# 198 OakLeaf Surgical Hospital

1000 OakLeaf Way Altoona, WI 54720 715-831-8130

Fiscal Year: Type:

01/01 to 12/31 GMS

County: Analysis Area: General Medical & Surgical

Eau Claire West Central (5A)

Volume Group:

Control: Corporation

		All GMS Ho	spitals	Analysis 5A	Area	Volume G	roup	FY 2023 vs	s. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									·
Adult Medical-Surgical	16.2%	61.5%	0.26	56.8%	0.29	13.7%	1.18	16.1%	1.01
Obstetrics	0.0%	41.1%	N/A	34.7%	N/A	0.0%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	95.3%	N/A	0.0%	N/A
Total Hospital	16.2%	61.6%	0.26	54.3%	0.30	19.0%	0.85	16.1%	1.01
Average Census (Patients)									
Adult Medical-Surgical	2.1	24.9	0.08	12.6	0.17	1.7	1.25	2.1	1.01
Obstetrics	0.0	5.0	N/A	2.6	N/A	0.0	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.3	N/A	0.0	N/A
Total Hospital	2.1	44.9	0.05	18.5	0.11	2.5	0.85	2.1	1.01
Average Length of Stay (Days)									
Adult Medical-Surgical	2.5	4.5	0.54	4.3	0.57	3.5	0.71	2.8	0.87
Obstetrics	0.0	2.4	N/A	2.3	N/A	0.0	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	0.0	N/A	3.2	N/A	0.0	N/A
Total Hospital	2.5	4.9	0.51	4.4	0.56	4.4	0.56	2.8	0.87
Surgical Operations					0.00				
Inpatient	309	989	0.31	358	0.86	63	4.94	272	1.14
Outpatient	13,466	4,208	3.20	2,715	4.96	1,640	8.21	15,090	0.89
Inpatient as % of All Surgeries	2.2%	19.0%	0.12	11.6%	0.19	3.7%	0.61	1.8%	1.27
Outpatient Visits					0.47	45.400			
Non-Emergency Visits	13,466	131,799	0.10	80,185	0.17 N/A	15,186	0.89	15,090	0.89
Emergency Visits	0	16,822	N/A	8,854	IN/A	3,910	N/A	0	N/A
Full-Time Equivalents (FTEs)				40.4	0.40	4.0			
Administrators	1.0	17.5	0.06	10.4	0.10	1.9	0.53	5.0	0.20
Nurses, Licensed	100.5	232.9	0.43	132.4	0.76	31.3	3.21	106.4	0.94
Ancillary Nursing Personnel	11.5	42.6	0.27	20.9	0.55	6.3	1.82	7.4	1.55
All Other Personnel	151.7	453.0	0.33	273.9	0.55 0.60	60.7	2.50	153.0	0.99
Total FTEs	264.7	746.0	0.35	437.6		100.2	2.64	271.7	0.97
FTEs per 100 Patient Census (Adjusted) Administrators	6.8	12.3	0.55	13.2	0.51	12.8	0.53	28.3	0.24
Nurses, Licensed	678.7	163.8	4.14	167.9	4.04	213.7	3.18	601.9	1.13
Ancillary Nursing Personnel	77.5	30.0	2.59	26.5	2.92	43.1	1.80	41.9	1.13
All Other Personnel	1,024.7	318.6	3.22	347.5	2.95	414.9	2.47	865.7	1.18
Total FTEs	1,787.7	524.6	3.41	555.1	3.22	684.6	2.61	1,537.8	1.16
Total Hospital:	Contract with:	027.0		care-certified S		00-1.0		Nursery:	1.10
Beds Set Up & Staffed 13	Health Maintenance	<u> </u>		verage Beds Us		0	Bassi		0
Doug oet op a otalieu 13	i icaitii iviaii iteilalitti	Voc	A	welaye Deus US	Ju	U	Dassi	iicto	U

Discharges 311 Inpatient Days 769

Organization (HMO) Preferred Provider Organization (PPO)

Yes Yes Discharges 0 Inpatient Days 0

Total Births 0 Newborn Days 0

# **198 OakLeaf Surgical Hospital** Altoona, WI 54720

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	13	311	769	16.2%	2.1	2.5
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	4	0	0	0	0.0%	0.0	0.0
Hospice	4	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	4	0	0	0	0.0%	0.0	0.0
Pediatric, acute	4	0	0	0	0.0%	0.0	0.0
Obstetrics	4	0	0	0	0.0%	0.0	0.0
Psychiatric	4	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	4	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	4	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	4	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	1	0	1.0	Surgical Personnel		11	17	20.4
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		4	5	7.0
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		0	3	2.0
Dental Hygienists	0	0	0.0	Occupational Therapists		0	0	0.0
Registered Nurses	39	103	100.5	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		0	0	0.0
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		0	0	0.0
Ancillary Nursing Personnel	4	12	11.5	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		1	1	1.7
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		25	14	33.8
Health Info Mgmt-Administrators/Technicians	12	2	13.3	All Other Personnel		51	16	59.4
Pharmacy Personnel	8	4	10.3					
Clinical Laboratory Personnel	2	7	4.1		Total	158	184	264.7

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

## 198 OakLeaf Surgical Hospital

Altoona, WI 54720			All GMS Ho	spitals	Analysis Ar	ea	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	5A Value	Ratio	1 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$80,927,260	35.5%	48.2%	0.74	51.7%	0.69	44.4%	0.80	35.9%	0.99
Medical Assistance	\$17,788,269	7.8%	14.2%	0.55	12.2%	0.64	14.1%	0.55	7.6%	1.02
Commercial	\$120,578,060	52.8%	32.4%	1.63	31.5%	1.68	37.2%	1.42	52.4%	1.01
All Other	\$8,874,509	3.9%	5.2%	0.74	4.7%	0.83	4.3%	0.91	4.1%	0.96
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$58,034,226	25.4%	37.1%	0.69	34.8%	0.73	25.2%	1.01	25.8%	0.99
Medical Assistance	\$16,120,255	7.1%	11.2%	0.63	8.8%	0.80	10.0%	0.71	6.9%	1.02
Commercial	\$35,159,642	15.4%	14.9%	1.03	10.5%	1.47	12.1%	1.28	14.4%	1.07
Charity Care	\$0	0.0%	0.7%	N/A	0.4%	N/A	0.3%	N/A	0.0%	N/A
Bad Debt	-\$690,194	-0.3%	0.8%	N/A	1.1%	N/A	0.8%	N/A	0.5%	N/A
All Other	\$5,600,442	2.5%	3.1%	0.78	3.0%	0.81	3.5%	0.71	2.5%	1.00
Total Deductions	\$114,224,371	50.1%	67.9%	0.74	58.7%	0.85	51.9%	0.97	50.0%	1.00
Other Revenue & Net Gains of	or Losses									
Other Revenue as % of Tota	al Revenue	0.0%	6.4%	0.00	4.2%	0.01	3.9%	0.01	0.0%	1.25
Net Gains/Losses as % of N	let Income	N/A	11.1%	N/A	33.8%	N/A	5.4%	N/A	N/A	N/A
Expenses as % of Total Expe										
Salary/Fringe Benefits	\$26,886,311	35.2%	41.6%	0.85	48.8%	0.72	47.1%	0.75	35.2%	1.00
Supplies & Services	\$41,139,141	53.8%	52.7%	1.02	46.5%	1.16	43.9%	1.23	53.4%	1.01
Capital Component	\$8,463,271	11.1%	5.7%	1.93	4.7%	2.36	9.0%	1.23	11.5%	0.97
Fiscal Statistics										
Operating Margin (%)		32.9%	6.4%	5.17	4.9%	6.74	7.7%	4.25	34.5%	0.95
Total Hospital Net Income (	%)	32.9%	7.1%	4.63	7.2%	4.58	8.1%	4.04	34.3%	0.96
Return on Equity (%)		48.7%	3.1%	15.93	1.3%	37.35	8.5%	5.71	50.3%	0.97
Current Ratio		4.6	2.9	1.61	1.1	4.10	2.4	1.91	2.4	1.94
Days in Net Patient Account	ts Receivable	67.7	85.9	0.79	210.1	0.32	60.0	1.13	65.5	1.03
Average Payment Period		33.4	125.5	0.27	460.7	0.07	45.4	0.74	60.6	0.55
Equity Financing (%)		63.3%	57.8%	1.10	38.6%	1.64	37.9%	1.67	53.8%	1.18
Long-Term Debt to Equity R	atio	0.4	0.4	1.13	0.9	0.48	1.0	0.43	0.6	0.77
Times Interest Earned		15.6	12.0	1.30	22.9	0.68	7.3	2.13	14.8	1.05
Total Asset Turnover		1.5	0.4	3.47	0.2	8.37	1.0	1.42	1.5	1.01
Average Age of Plant (Years		7.0	19.6	0.36	56.0	0.13	5.6	1.25	6.9	1.02
Increase (Decrease) Total N		4.9%	3.9%	1.25	7.4%	0.67	7.6%	0.65	14.3%	0.35
Outpatient Gross Revenue	(% of Total GPR)	85.8%	67.6%	1.27	76.6%	1.12	83.4%	1.03	88.2%	0.97
Net Revenue Statistics										
Inpatient Net Revenue per I		\$52,620	\$19,469	2.70	\$17,024	3.09	\$20,257	2.60	\$49,505	1.06
Inpatient Net Revenue per I		\$21,281	\$3,859	5.51	\$3,633	5.86	\$3,306	6.44	\$17,495	1.22
Outpatient Net Revenue per	r Visit	\$7,195	\$875	8.22	\$979	7.35	\$992	7.25	\$6,375	1.13
Income Stat				ssets			Liabili	ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$228,168,098		sh Equivalents		\$5,538,923		nt Liabilities			5,548,857
Less Deductions	\$114,224,371		Receivables		\$21,147,597	,	Term Debt		\$21	1,622,909
Net Patient Revenue	\$113,943,727	Other Rece	eivables		\$0		Liabilities			\$0
Plus Other Revenue	\$33,507						total		\$28	3,171,766
Total Revenue	\$113,977,234		lings & Equipmer	nt (Net)	\$33,227,734					
Less Expenses	\$76,488,723				\$16,943,175	\$16,943,175 Unrestricted Fund Balance		\$48	3,685,664	
Non-Operating Gains/Losses	-\$21,452						icted Fund Bala			\$0
Net Income	\$37,467,059	Total Asset	S		\$76,857,429	Total	Liabilities & Fun	id Balance	\$76	5,857,430

# 001 Amery Regional Medical Center

265 Griffin Street East Amery, WI 54001 715-268-8000

Fiscal Year: Type:

Control:

01/01 to 12/31 GMS

Critical Access Hospital Other Not-For-Profit

Analysis Area:

County:

West Central (5A)

Polk

Volume Group:

			spitals	Analysis <i>i</i> 5A	Area	Volume G 4	roup	FY 2023 vs	. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	64.5%	61.5%	1.05	56.8%	1.14	42.9%	1.50	44.1%	1.46
Obstetrics	19.5%	41.1%	0.48	34.7%	0.02	20.5%	0.95	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	76.2%	61.6%	1.24	54.3%	1.40	39.2%	1.94	68.7%	1.11
Average Census (Patients)									
Adult Medical-Surgical	6.4	24.9	0.26	12.6	0.51	9.2	0.70	7.5	0.86
Obstetrics	0.6	5.0	0.12	2.6	0.22	1.1	0.53	0.6	1.00
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	13.0	44.9	0.29	18.5	0.70	12.6	1.03	13.7	0.94
Average Length of Stay (Days)									
Adult Medical-Surgical	3.3	4.5	0.72	4.3	0.76	3.7	0.87	3.6	0.90
Obstetrics	2.2	2.4	0.89	2.3	0.95	2.0	1.06	2.0	1.09
Pediatrics	0.0	3.8	N/A	0.0	N/A	2.0	N/A	0.0	N/A
Total Hospital	4.1	4.9	0.84	4.4	0.92	3.8	1.08	4.2	0.97
Surgical Operations									
Inpatient	120	989	0.12	358	0.34	224	0.54	114	1.05
Outpatient	1,449	4,208	0.34	2,715	0.53	2,033	0.71	1,672	0.87
Inpatient as % of All Surgeries	7.6%	19.0%	0.40	11.6%	0.66	9.9%	0.77	6.4%	1.20
Outpatient Visits									
Non-Emergency Visits	86,275	131,799	0.65	80,185	1.08	77,115	1.12	90,207	0.96
Emergency Visits	7,609	16,822	0.45	8,854	0.86	11,550	0.66	7,743	0.98
Full-Time Equivalents (FTEs)									
Administrators	3.0	17.5	0.17	10.4	0.29	10.6	0.28	5.0	0.60
Nurses, Licensed	83.6	232.9	0.36	132.4	0.63	97.4	0.86	74.1	1.13
Ancillary Nursing Personnel	17.4	42.6	0.41	20.9	0.83	15.0	1.16	16.6	1.05
All Other Personnel	193.1	453.0	0.43	273.9	0.70	210.0	0.92	188.1	1.03
Total FTEs	297.1	746.0	0.40	437.6	0.68	333.0	0.89	283.8	1.05
FTEs per 100 Patient Census (Adjusted)									
Administrators	3.8	12.3	0.31	13.2	0.29	15.0	0.25	6.2	0.61
Nurses, Licensed	105.7	163.8	0.65	167.9	0.63	138.1	0.77	92.1	1.15
Ancillary Nursing Personnel	22.0	30.0	0.73	26.5	0.83	21.2	1.04	20.7	1.06
All Other Personnel	244.1	318.6	0.77	347.5	0.70	297.9	0.82	233.7	1.04
Total FTEs	375.7	524.6	0.72	555.1	0.68	472.2	0.80	352.7	1.06

Total Hospital: Beds Set Up & Staffed 17 Discharges . 1,162 Inpatient Days 4,728 Contract with: Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

Yes Yes Medicare-certified Swing Beds: Average Beds Used Discharges Inpatient Days

2 37 506

Newborn Nursery: Bassinets Total Births Newborn Days 170

0

95

# **001 Amery Regional Medical Center** Amery, WI 54001

,,		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	10	722	2,353	64.5%	6.4	3.3
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	3	99	214	19.5%	0.6	2.2
Psychiatric	1	4	341	2,161	148.0%	5.9	6.3
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	3	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0
Burn Care	3	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	3	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	3	0	3.0	Surgical Personnel		1	2	2.6
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		6	3	8.4
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		3	0	3.0
Dental Hygienists	0	0	0.0	Occupational Therapists		0	4	3.0
Registered Nurses	40	63	80.0	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		5	2	7.5
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		0	1	8.0
Ancillary Nursing Personnel	4	20	17.4	Recreational Therapists		0	0	0.0
Physician Assistants	1	0	1.0	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	3	1	3.7	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		23	10	28.9
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		72	37	96.4
Pharmacy Personnel	2	6	6.1					
Clinical Laboratory Personnel	7	3	9.2		Total	193	157	297.1

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 001 Amery Regional Medical Center

Amery, WI 54001			All GMS Ho	spitals	Analysis Are	ea	Volume Gr	roup	FY 2023 vs. 2022	
Selected Financial Statistics		FY 2023	Value	Ratio	5A Value	Ratio	4 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total										
Medicare	\$78,542,605	52.0%	48.2%	1.08	51.7%	1.01	47.9%	1.09	52.4%	0.99
Medical Assistance	\$21,546,026	14.3%	14.2%	1.00	12.2%	1.17	13.8%	1.03	13.8%	1.03
Commercial	\$45,142,537	29.9%	32.4%	0.92	31.5%	0.95	33.5%	0.89	30.9%	0.97
All Other	\$5,866,174	3.9%	5.2%	0.74	4.7%	0.83	4.8%	0.81	3.0%	1.31
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$38,314,158	25.4%	37.1%	0.68	34.8%	0.73	33.7%	0.75	25.3%	1.00
Medical Assistance	\$12,004,774	7.9%	11.2%	0.71	8.8%	0.90	10.5%	0.76	8.3%	0.96
Commercial	\$14,441,578	9.6%	14.9%	0.64	10.5%	0.91	14.1%	0.68	9.7%	0.99
Charity Care	\$2,075,034	1.4%	0.7%	1.88	0.4%	3.65	0.6%	2.24	0.7%	1.99
Bad Debt	\$1,581,719	1.0%	0.8%	1.24	1.1%	0.92	1.0%	1.01	1.0%	1.08
All Other	\$6,570,508	4.3%	3.1%	1.39	3.0%	1.43	2.9%	1.49	4.1%	1.06
Total Deductions	\$74,987,771	49.6%	67.9%	0.73	58.7%	0.85	62.8%	0.79	49.0%	1.01
Other Revenue & Net Gains o	r Losses									
Other Revenue as % of Tota		0.6%	6.4%	0.10	4.2%	0.15	6.2%	0.10	1.0%	0.62
Net Gains/Losses as % of N	et Income	82.1%	11.1%	7.42	33.8%	2.43	28.7%	2.86	N/A	N/A
Expenses as % of Total Exper	nses									
Salary/Fringe Benefits	\$50,239,614	66.3%	41.6%	1.59	48.8%	1.36	47.2%	1.40	63.0%	1.05
Supplies & Services	\$21,919,379	28.9%	52.7%	0.55	46.5%	0.62	46.1%	0.63	30.8%	0.94
Capital Component	\$3,672,883	4.8%	5.7%	0.84	4.7%	1.03	6.7%	0.73	6.3%	0.77
Fiscal Statistics										
Operating Margin (%)		1.0%	6.4%	0.16	4.9%	0.21	6.7%	0.15	4.5%	0.23
Total Hospital Net Income (9	<b>%</b> )	5.4%	7.1%	0.76	7.2%	0.75	9.1%	0.59	2.3%	2.35
Return on Equity (%)	,	7.0%	3.1%	2.27	1.3%	5.33	4.6%	1.51	2.6%	2.65
Current Ratio		3.7	2.9	1.28	1.1	3.26	14.3	0.26	2.5	1.45
Days in Net Patient Account	s Receivable	51.5	85.9	0.60	210.1	0.25	49.3	1.05	42.4	1.21
Average Payment Period		27.6	125.5	0.22	460.7	0.06	35.0	0.79	55.8	0.50
Equity Financing (%)		67.2%	57.8%	1.16	38.6%	1.74	57.4%	1.17	53.5%	1.26
Long-Term Debt to Equity R	atio	0.3	0.4	0.89	0.9	0.38	0.1	2.73	0.5	0.70
Times Interest Earned		10.2	12.0	0.85	22.9	0.44	16.7	0.61	4.1	2.51
Total Asset Turnover		1.2	0.4	2.90	0.2	6.98	0.5	2.51	1.2	1.06
Average Age of Plant (Years	3)	20.4	19.6	1.04	56.0	0.36	11.3	1.81	15.3	1.33
Increase (Decrease) Total N		2.6%	3.9%	0.67	7.4%	0.36	3.0%	0.89	8.2%	0.32
Outpatient Gross Revenue (		83.6%	67.6%	1.24	76.6%	1.09	82.2%	1.02	82.9%	1.01
Net Revenue Statistics									<del></del>	
Inpatient Net Revenue per D	)ischarge	\$12,608	\$19,469	0.65	\$17.024	0.74	\$12.086	1.04	\$12,760	0.99
Inpatient Net Revenue per D		\$2,878	\$3,859	0.75	\$3,633	0.79	\$3,093	0.93	\$2,871	1.00
Outpatient Net Revenue per		\$666	\$875	0.76	\$979	0.68	\$740	0.90	\$609	1.09
Income State		;			ΨΟΙΟ	;	•		d Balances	1.00
	\$151,097,342	Cach & Ca		sets	¢0 012 122	Curro	ent Liabilities	lies & Full		5 560 019
Gross Patient Revenue (GPR) Less Deductions			sh Equivalents		\$8,013,123					5,560,018
Net Patient Revenue	\$74,987,771 \$76,100,571		Receivables		\$10,741,020 \$431,300	, •	-Term Debt			1,539,389
	\$76,109,571	Other Rece	eivables		\$431,390		r Liabilities			\$184,842
Plus Other Revenue Total Revenue	\$492,049 \$76,601,631	land Duild	lingo 9 Equipmen	ot (Nlot)	¢20 620 244	Sub	ototal		\$20	),284,249
	\$76,601,621		lings & Equipmer	ıı (ivei)	\$20,638,341	Llore	atriated Fund Da	lanca	Φ 4.4	1 606 704
Less Expenses	\$75,831,876	Other Asse	ıs		\$22,067,167		stricted Fund Ba		\$41	1,606,791
Non-Operating Gains/Losses	\$3,537,638	Total A 1	_		<b>#</b> 04.004.044		icted Fund Balaı		60	\$0
Net Income	\$4,307,383	Total Asset	S		\$61,891,041	iotal	Liabilities & Fun	a Balance	\$61	1,891,040

## 002 Aspirus Langlade Hospital

112 East Fifth Avenue Antigo, WI 54409 715-623-2331 Fiscal Year: Type:

Control:

07/01 to 06/30 GMS

Critical Access Hospital Religious Organization County: Analysis Area:

Langlade North Central (6)

Volume Group: 4

		All GMS Ho	ospitals	Analysis	Area	Volume G	iroup	FY 2023 vs	2022
				6		4			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	59.0%	61.5%	0.96	56.9%	1.04	42.9%	1.38	72.5%	0.81
Obstetrics	15.7%	41.1%	0.38	33.7%	0.03	20.5%	0.76	14.6%	1.08
Pediatrics	0.0%	67.0%	N/A	64.1%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	41.7%	61.6%	0.68	51.1%	0.82	39.2%	1.06	49.9%	0.83
Average Census (Patients)									
Adult Medical-Surgical	8.3	24.9	0.33	14.9	0.56	9.2	0.90	10.2	0.81
Obstetrics	0.9	5.0	0.19	3.0	0.31	1.1	0.85	0.9	1.08
Pediatrics	0.0	1.7	N/A	2.6	N/A	0.0	N/A	0.0	N/A
Total Hospital	10.0	44.9	0.22	28.6	0.35	12.6	0.80	12.0	0.83
Average Length of Stay (Days)									
Adult Medical-Surgical	4.2	4.5	0.93	4.7	0.91	3.7	1.14	4.9	0.87
Obstetrics	2.2	2.4	0.91	2.4	0.93	2.0	1.08	1.7	1.30
Pediatrics	0.0	3.8	N/A	4.1	N/A	2.0	N/A	0.0	N/A
Total Hospital	3.9	4.9	0.80	4.1	0.93	3.8	1.03	4.3	0.90
Surgical Operations									
Inpatient	151	989	0.15	1,050	0.14	224	0.68	165	0.92
Outpatient	3,077	4,208	0.73	4,075	0.76	2,033	1.51	2,894	1.06
Inpatient as % of All Surgeries	4.7%	19.0%	0.25	20.5%	0.23	9.9%	0.47	5.4%	0.87
Outpatient Visits									
Non-Emergency Visits	49,052	131,799	0.37	89,194	0.55	77,115	0.64	52,300	0.94
Emergency Visits	10,916	16,822	0.65	12,167	0.90	11,550	0.95	10,889	1.00
Full-Time Equivalents (FTEs)									
Administrators	20.0	17.5	1.14	21.2	0.94	10.6	1.89	23.9	0.84
Nurses, Licensed	51.6	232.9	0.22	219.5	0.23	97.4	0.53	76.8	0.67
Ancillary Nursing Personnel	10.5	42.6	0.25	62.9	0.17	15.0	0.70	15.2	0.69
All Other Personnel	153.7	453.0	0.34	424.5	0.36	210.0	0.73	180.7	0.85
Total FTEs	235.8	746.0	0.32	728.1	0.32	333.0	0.71	296.5	0.80
FTEs per 100 Patient Census (Adjusted)									
Administrators	23.9	12.3	1.95	16.3	1.47	15.0	1.59	25.2	0.95
Nurses, Licensed	61.7	163.8	0.38	168.3	0.37	138.1	0.45	81.0	0.76
Ancillary Nursing Personnel	12.6	30.0	0.42	48.2	0.26	21.2	0.59	16.0	0.79
All Other Personnel	184.0	318.6	0.58	325.5	0.57	297.9	0.62	190.5	0.97
Total FTEs	282.2	524.6	0.54	558.3	0.51	472.2	0.60	312.7	0.90
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	Nurserv:	

Total Hospital:

Beds Set Up & Staffed 24

Discharges 941

Inpatient Days 3,649

Contract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

Yes Yes Medicare-certified Swing Beds: Average Beds Used Discharges Inpatient Days

Newborn Nursery:
1 Bassinets
27 Total Births
277 Newborn Days

5

156

281

# **002 Aspirus Langlade Hospital** Antigo, WI 54409

0 /		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	14	709	3,013	59.0%	8.3	4.2
Orthopedic	4	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	4	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	4	0	0	0	0.0%	0.0	0.0
Other Acute	4	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	6	156	343	15.7%	0.9	2.2
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	4	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	1	4	78	293	20.1%	0.8	3.8
Cardiac Intensive Unit	4	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	4	0	0	0	0.0%	0.0	0.0
Burn Care	4	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	4	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	4	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	4	0	0	0	0.0%	0.0	0.0
Other Intensive Care	4	0	0	0	0.0%	0.0	0.0
Subacute care	4	0	0	0	0.0%	0.0	0.0
Other inpatient	4	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	20	0	20.0	Surgical Personnel		2	2	3.4
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		12	8	18.1
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		4	1	4.6
Dental Hygienists	0	0	0.0	Occupational Therapists		2	3	3.9
Registered Nurses	33	35	51.6	Occupational Therapy Assistants/Aides		0	2	0.3
Certified Nurse Midwives	0	0	0.0	Physical Therapists		2	2	3.5
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		1	1	1.5
Ancillary Nursing Personnel	3	14	10.5	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	2	1.7
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		13	19	24.7
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		45	38	69.0
Pharmacy Personnel	3	6	6.8					
Clinical Laboratory Personnel	10	5	13.0		Total	152	141	235.8

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

## 002 Aspirus Langlade Hospital

Antigo, WI 54409			All GMS Hos	spitals	Analysis Are	ea	Volume Gr	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	6 Value	Ratio	4 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$133,016,580	52.6%	48.2%	1.09	51.9%	1.01	47.9%	1.10	52.4%	1.00
Medical Assistance	\$38,131,260	15.1%	14.2%	1.06	13.6%	1.11	13.8%	1.09	14.3%	1.06
Commercial	\$66,215,430	26.2%	32.4%	0.81	28.8%	0.91	33.5%	0.78	27.0%	0.97
All Other	\$15,725,850	6.2%	5.2%	1.19	5.7%	1.09	4.8%	1.30	6.3%	0.98
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$90,034,344	35.6%	37.1%	0.96	38.3%	0.93	33.7%	1.06	33.5%	1.06
Medical Assistance	\$29,160,692	11.5%	11.2%	1.03	10.8%	1.07	10.5%	1.10	10.6%	1.09
Commercial	\$19,398,928	7.7%	14.9%	0.51	10.2%	0.75	14.1%	0.54	7.4%	1.04
Charity Care	\$1,635,614	0.6%	0.7%	0.89	0.5%	1.34	0.6%	1.06	0.7%	0.90
Bad Debt	\$1,420,018	0.6%	0.8%	0.66	0.7%	0.84	1.0%	0.54	0.4%	1.33
All Other	\$9,693,814	3.8%	3.1%	1.22	3.7%	1.03	2.9%	1.31	3.7%	1.05
Total Deductions	\$151,343,410	59.8%	67.9%	0.88	64.1%	0.93	62.8%	0.95	56.3%	1.06
Other Revenue & Net Gains of	•									
Other Revenue as % of Tota		8.7%	6.4%	1.36	3.3%	2.65	6.2%	1.39	7.8%	1.11
Net Gains/Losses as % of N	let Income	45.3%	11.1%	4.09	43.0%	1.05	28.7%	1.58	N/A	N/A
Expenses as % of Total Expe	nses									
Salary/Fringe Benefits	\$41,881,518	43.5%	41.6%	1.05	38.8%	1.12	47.2%	0.92	44.6%	0.98
Supplies & Services	\$49,230,763	51.1%	52.7%	0.97	56.2%	0.91	46.1%	1.11	49.8%	1.03
Capital Component	\$5,144,532	5.3%	5.7%	0.93	4.9%	1.09	6.7%	0.80	5.7%	0.94
Fiscal Statistics	•									
Operating Margin (%)		13.6%	6.4%	2.14	1.4%	9.52	6.7%	2.04	17.0%	0.80
Total Hospital Net Income (	%)	22.4%	7.1%	3.15	2.5%	9.01	9.1%	2.46	3.5%	6.45
Return on Equity (%)	,	8.7%	3.1%	2.84	0.6%	15.67	4.6%	1.89	1.2%	7.13
Current Ratio		12.4	2.9	4.33	1.0	11.92	14.3	0.87	11.6	1.07
Days in Net Patient Account	ts Receivable	60.0	85.9	0.70	174.2	0.34	49.3	1.22	61.5	0.98
Average Payment Period		52.6	125.5	0.42	378.0	0.14	35.0	1.50	49.3	1.07
Equity Financing (%)		88.9%	57.8%	1.54	34.7%	2.56	57.4%	1.55	87.8%	1.01
Long-Term Debt to Equity R	atio	0.1	0.4	0.19	1.1	0.07	0.1	0.58	0.1	0.87
Times Interest Earned		32.1	12.0	2.67	5.7	5.64	16.7	1.92	4.9	6.61
Total Asset Turnover		0.3	0.4	0.82	0.2	1.58	0.5	0.71	0.4	0.85
Average Age of Plant (Years	s)	14.7	19.6	0.75	39.8	0.37	11.3	1.30	13.4	1.09
Increase (Decrease) Total N	let Patient Revenue	-7.3%	3.9%	N/A	3.0%	N/A	3.0%	N/A	2.0%	N/A
Outpatient Gross Revenue	(% of Total GPR)	87.6%	67.6%	1.30	73.4%	1.19	82.2%	1.07	87.6%	1.00
Net Revenue Statistics	• • • • • • • • • • • • • • • • • • • •									
Inpatient Net Revenue per [	Discharge	\$11,660	\$19,469	0.60	\$16,243	0.72	\$12,086	0.96	\$19,734	0.59
Inpatient Net Revenue per [	Day	\$2,739	\$3,859	0.71	\$3,215	0.85	\$3,093	0.89	\$4,550	0.60
Outpatient Net Revenue per	r Visit	\$1,532	\$875	1.75	\$1,234	1.24	\$740	2.07	\$1,430	1.07
Income Stat	ement		As	sets		:	Liabili	ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$253,089,120	Cash & Ca	sh Equivalents		\$131,186,687	Curre	nt Liabilities		\$13	3,267,976
Less Deductions	\$151,343,410		t Receivables		\$16,715,794	Long-	Term Debt			1,089,928
Net Patient Revenue	\$101,745,710	Other Rece			\$6,031,956	, •	Liabilities			,210,486
Plus Other Revenue	\$9,680,559	:					total			5,568,390
Total Revenue	\$111,426,271	Land, Build	lings & Equipmen	nt (Net)	\$43,147,409				•	
Less Expenses	\$96,256,813	Other Asse		. ,	\$121,958,352		stricted Fund Ba	lance	\$283	3,471,808
Non-Operating Gains/Losses	\$12,556,928	-					icted Fund Balaı	nce		\$0
Net Income	\$27,726,386	Total Asset	S		\$319,040,198	Total	Liabilities & Fun	d Balance	\$319	0,040,198

#### 004 Ascension NE Wisconsin - St. Elizabeth Campus

1506 South Oneida Street Appleton, WI 54915

920-738-2000

Fiscal Year: 07/01 to 06/30

Type: GMS

Control:

General Medical & Surgical Religious Organization

County: Analysis Area:

Outagamie Lake Winnebago (3)

Vol

•		
ume	Group:	7

		All GMS Ho	ospitals	Analysis	Area	Volume G	roup	FY 2023 vs.	. 2022
				3		7			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	73.4%	61.5%	1.19	60.2%	1.22	75.8%	0.97	73.8%	0.99
Obstetrics	38.0%	41.1%	0.93	34.1%	0.22	51.5%	0.74	28.8%	1.32
Pediatrics	20.9%	67.0%	0.31	39.5%	0.53	55.6%	0.38	12.7%	1.65
Total Hospital	67.8%	61.6%	1.10	57.4%	1.18	70.4%	0.96	60.2%	1.13
Average Census (Patients)									
Adult Medical-Surgical	44.0	24.9	1.77	23.5	1.88	100.5	0.44	44.3	0.99
Obstetrics	7.6	5.0	1.52	4.7	1.61	13.4	0.57	7.5	1.02
Pediatrics	1.9	1.7	1.10	0.5	3.57	4.8	1.10	1.1	1.65
Total Hospital	102.3	44.9	2.28	34.4	2.97	190.9	0.54	104.1	0.98
Average Length of Stay (Days)									
Adult Medical-Surgical	5.1	4.5	1.12	4.0	1.26	4.8	1.05	5.1	1.01
Obstetrics	2.4	2.4	0.98	2.4	1.00	2.5	0.95	2.3	1.02
Pediatrics	3.4	3.8	0.90	3.3	1.03	4.2	0.82	2.6	1.33
Total Hospital	4.8	4.9	0.99	4.2	1.14	5.2	0.93	4.8	0.99
Surgical Operations									
Inpatient	1,915	989	1.94	966	1.98	3,644	0.53	1,828	1.05
Outpatient	12,789	4,208	3.04	5,983	2.14	11,922	1.07	12,364	1.03
Inpatient as % of All Surgeries	13.0%	19.0%	0.68	13.9%	0.94	23.4%	0.56	12.9%	1.01
Outpatient Visits									
Non-Emergency Visits	254,782	131,799	1.93	87,094	2.93	419,931	0.61	279,409	0.91
Emergency Visits	30,901	16,822	1.84	15,140	2.04	42,605	0.73	30,335	1.02
Full-Time Equivalents (FTEs)									
Administrators	26.0	17.5	1.49	11.2	2.32	59.1	0.44	28.0	0.93
Nurses, Licensed	399.4	232.9	1.71	165.8	2.41	886.0	0.45	347.6	1.15
Ancillary Nursing Personnel	94.0	42.6	2.21	14.8	6.36	175.9	0.53	2.4	39.51
All Other Personnel	296.3	453.0	0.65	252.7	1.17	1,728.4	0.17	406.9	0.73
Total FTEs	815.6	746.0	1.09	444.5	1.84	2,849.5	0.29	784.9	1.04
FTEs per 100 Patient Census (Adjusted)									
Administrators	8.2	12.3	0.66	9.5	0.86	11.2	0.73	9.1	0.90
Nurses, Licensed	125.4	163.8	0.77	140.0	0.90	167.8	0.75	112.5	1.12
Ancillary Nursing Personnel	29.5	30.0	0.98	12.5	2.37	33.3	0.89	0.8	38.35
All Other Personnel	93.1	318.6	0.29	213.4	0.44	327.4	0.28	131.6	0.71
Total FTEs	256.2	524.6	0.49	375.4	0.68	539.8	0.47	253.9	1.01
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	Nursery:	

Beds Set Up & Staffed 151 Discharges 7,774 Inpatient Days 37,350

Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

Yes Yes Average Beds Used Discharges Inpatient Days

0 27 Bassinets 0 **Total Births** 1,172 0 **Newborn Days** 1,944

## 004 Ascension NE Wisconsin - St. Elizabeth Campus

Appleton, WI 54915

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	60	3,158	16,078	73.4%	44.0	5.1
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	5	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	2	0	0	0	0.0%	0.0	0.0
Pediatric, acute	1	9	202	686	20.9%	1.9	3.4
Obstetrics	1	20	1,173	2,777	38.0%	7.6	2.4
Psychiatric	1	24	1,538	6,430	73.4%	17.6	4.2
Alcoholism/chemical dependency	2	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0
Burn Care	3	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	26	1,542	8,470	89.3%	23.2	5.5
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	1	12	161	2,909	66.4%	8.0	18.1
Other Intensive Care	2	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	26	1	26.0	Surgical Personnel		28	17	37.4
Physicians & Dentists	6	0	6.0	Radiological Services Personnel		26	28	37.1
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		10	5	11.4
Dental Hygienists	0	0	0.0	Occupational Therapists		4	7	6.1
Registered Nurses	290	211	396.0	Occupational Therapy Assistants/Aides		3	3	3.5
Certified Nurse Midwives	0	0	0.0	Physical Therapists		5	8	6.4
Licensed Practical Nurses	1	4	3.4	Physical Therapy Assistants/Aides		1	2	1.0
Ancillary Nursing Personnel	65	80	94.0	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		6	6	9.2
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		56	27	67.1
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		55	20	65.3
Pharmacy Personnel	30	7	32.5					
Clinical Laboratory Personnel	0	0	0.0		Total	621	436	815.6

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 004 Ascension NE Wisconsin - St. Elizabeth Campus

Appleton, WI 54915	·		All GMS Hos	spitals	Analysis Are	a	Volume Gr	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	3 Value	Ratio	7 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$404,451,898	51.9%	48.2%	1.08	49.9%	1.04	48.7%	1.06	49.4%	1.05
Medical Assistance	\$91,377,480	11.7%	14.2%	0.82	11.2%	1.04	13.0%	0.90	12.4%	0.95
Commercial	\$247,315,974	31.7%	32.4%	0.98	35.7%	0.89	32.4%	0.98	33.0%	0.96
All Other	\$36,816,628	4.7%	5.2%	0.90	3.1%	1.50	5.9%	0.80	5.2%	0.91
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$292,801,689	37.5%	37.1%	1.01	36.8%	1.02	38.0%	0.99	34.6%	1.08
Medical Assistance	\$58,281,038	7.5%	11.2%	0.67	8.8%	0.85	10.4%	0.72	8.1%	0.93
Commercial	\$115,472,519	14.8%	14.9%	0.99	16.3%	0.91	15.8%	0.94	12.4%	1.19
Charity Care	\$6,461,937	0.8%	0.7%	1.13	0.8%	1.07	0.8%	1.03	0.7%	1.14
Bad Debt	\$9,246,950	1.2%	0.8%	1.40	0.7%	1.60	0.8%	1.53	1.3%	0.92
All Other	\$17,671,129	2.3%	3.1%	0.72	1.8%	1.27	3.4%	0.67	4.4%	0.51
Total Deductions	\$499,935,262	64.1%	67.9%	0.94	65.2%	0.98	69.2%	0.93	61.5%	1.04
Other Revenue & Net Gains of										
Other Revenue as % of Total		2.6%	6.4%	0.40	2.4%	1.05	7.4%	0.35	0.3%	9.34
Net Gains/Losses as % of N		N/A	11.1%	N/A	16.2%	N/A	7.6%	N/A	9.1%	N/A
Expenses as % of Total Expe										
Salary/Fringe Benefits	\$80,936,938	30.5%	41.6%	0.73	38.2%	0.80	40.0%	0.76	33.1%	0.92
Supplies & Services	\$172,274,922;	65.0%	52.7%	1.23	56.2%	1.16	54.9%	1.18	62.1%	1.05
Capital Component	\$12,027,453	4.5%	5.7%	0.79	5.6%	0.80	5.1%	0.89	4.8%	0.95
Fiscal Statistics	μ						9. 1./9		!	
Operating Margin (%)		7.7%	6.4%	1.21	11.1%	0.69	5.8%	1.32	10.3%	0.75
Total Hospital Net Income (9	%)	7.7%	7.1%	1.08	13.0%	0.59	6.3%	1.23	11.3%	0.68
Return on Equity (%)	,,,,	11.0%	3.1%	3.60	9.2%	1.19	4.7%	2.37	16.5%	0.67
Current Ratio		4.7	2.9	1.63	27.3	0.17	5.7	0.82	2.2	2.11
Days in Net Patient Account	s Receivable	55.7	85.9	0.65	50.2	1.11	57.7	0.02	47.9	1.16
Average Payment Period	3 Neceivable	19.9	125.5	0.05	13.9	1.43	46.2	0.43	34.9	0.57
Equity Financing (%)		76.2%	57.8%	1.32	94.3%	0.81	72.7%	1.05	71.1%	1.07
Long-Term Debt to Equity R	atio	0.0	0.4	N/A	0.0	N/A	0.2	N/A	0.0	N/A
Times Interest Earned	allo	0.0	12.0	N/A	761.1	N/A	12.2	N/A	0.0	N/A
Total Asset Turnover		1.4	0.4	3.35	0.7	2.06	0.7	1.94	1.4	0.99
Average Age of Plant (Years	. \	11.1	19.6	0.57	8.8	1.27	13.4	0.83	10.0	1.11
Increase (Decrease) Total N Outpatient Gross Revenue (		-1.9%	3.9%	N/A	5.6% 71.7%	N/A	3.5%	N/A	5.2%	N/A
	% of Iolai GPR)	67.9%	67.6%	1.01	11.170	0.95	62.1%	1.09	66.6%	1.02
Net Revenue Statistics	Nia ala anno	<b>#40.700</b>	¢40.400	0.74	<b>#40 440</b>	4.05	<b>600.450</b>	0.00	<b>#44 400</b>	0.00
Inpatient Net Revenue per D		\$13,798	\$19,469	0.71	\$13,116	1.05	\$22,156	0.62	\$14,438	0.96
Inpatient Net Revenue per D		\$2,879	\$3,859	0.75	\$3,156	0.91	\$4,083	0.71	\$3,012	0.96
Outpatient Net Revenue per	VISIT	\$637	\$875	0.73	\$911	0.70	\$987	0.65	\$586	1.09
Income Stat			_	sets		:		ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$779,961,980		sh Equivalents		\$4,843		nt Liabilities		\$13	3,927,763
_ess Deductions	\$499,935,262		Receivables		\$42,722,937	, •	Term Debt			\$0
Net Patient Revenue	\$280,026,718	Other Rece	eivables		\$1,156,829		Liabilities			3,784,659
Plus Other Revenue	\$7,349,291	:				Sub	total		\$47	7,712,422
Total Revenue	\$287,376,006	Land, Build	lings & Equipmen	nt (Net)	\$128,894,006	:				
Less Expenses	\$265,239,313	Other Asse	ts		\$27,677,785	Unres	stricted Fund Ba	lance	\$152	2,743,981
Non-Operating Gains/Losses	-\$65,567	:				Restr	icted Fund Balaı	nce		\$0
Net Income	\$22,071,127	Total Asset	S		\$200,456,400	Total	Liabilities & Fun	d Balance	\$200	,456,402

# 338 ThedaCare Medical Center Orthopedics, Spine and Pain

2400 E Capitol Drive Appleton, WI 54911 Fiscal Year: 01/01 to 12/31

Type: GMS

General Medical & Surgical

County: Outagamie

Analysis Area: Lake Winnebago (3)

Volume Group: 2

Control:	Other Not-For-Profit
----------	----------------------

		All GMS Ho	spitals	Analysis	Area	Volume G	Group	FY 2023	VS.
				3		2			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY	Ratio
Occupancy Rate (%)									·
Adult Medical-Surgical	0.0%	61.5%	N/A	60.2%	N/A	19.5%	N/A	0.0%	N/A
Obstetrics	0.0%	41.1%	N/A	34.1%	N/A	12.6%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	39.5%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	9.7%	61.6%	0.16	57.4%	0.17	19.6%	0.49	0.0%	N/A
Average Census (Patients)									
Adult Medical-Surgical	0.0	24.9	N/A	23.5	N/A	2.6	N/A	0.0	N/A
Obstetrics	0.0	5.0	N/A	4.7	N/A	0.5	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	0.5	N/A	0.0	N/A	0.0	N/A
Total Hospital	1.2	44.9	0.03	34.4	0.03	2.9	0.40	0.0	N/A
Average Length of Stay (Days)									
Adult Medical-Surgical	0.0	4.5	N/A	4.0	N/A	3.6	N/A	0.0	N/A
Obstetrics	0.0	2.4	N/A	2.4	N/A	1.8	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	3.3	N/A	0.0	N/A	0.0	N/A
Total Hospital	1.2	4.9	0.25	4.2	0.29	3.2	0.38	0.0	N/A
Surgical Operations									
Inpatient	345	989	0.35	966	0.36	169	2.04	0	N/A
Outpatient	7,914	4,208	1.88	5,983	1.32	1,744	4.54	0	N/A
Inpatient as % of All Surgeries	4.2%	19.0%	0.22	13.9%	0.30	8.9%	0.47	0.0%	N/A
Outpatient Visits									
Non-Emergency Visits	26,477	131,799	0.20	87,094	0.30	28,500	0.93	0	N/A
Emergency Visits	0	16,822	N/A	15,140	N/A	5,439	N/A	0	N/A
Full-Time Equivalents (FTEs)									
Administrators	4.0	17.5	0.23	11.2	0.36	5.9	0.68	0.0	N/A
Nurses, Licensed	44.2	232.9	0.19	165.8	0.27	39.4	1.12	0.0	N/A
Ancillary Nursing Personnel	1.0	42.6	0.02	14.8	0.07	6.0	0.17	0.0	N/A
All Other Personnel	96.5	453.0	0.21	252.7	0.38	78.1	1.24	0.0	N/A
Total FTEs	145.7	746.0	0.20	444.5	0.33	129.4	1.13	0.0	N/A
FTEs per 100 Patient Census (Adjusted)									
Administrators	40.8	12.3	3.32	9.5	4.31	29.9	1.37	0.0	N/A
Nurses, Licensed	451.1	163.8	2.75	140.0	3.22	199.9	2.26	0.0	N/A
Ancillary Nursing Personnel	10.2	30.0	0.34	12.5	0.82	30.4	0.34	0.0	N/A
All Other Personnel	984.9	318.6	3.09	213.4	4.62	396.6	2.48	0.0	N/A
Total FTEs	1,487.0	524.6	2.83	375.4	3.96	656.8	2.26	0.0	N/A
Total Hospital:	Contract with:			care-certified Sv				Nursery:	
Beds Set Up & Staffed 12	Health Maintenance	) Voc	Α	verage Beds Us	ed	0	Bassi	nets	0

Beds Set Up & Discharges Average Bed Discharges Yes 346 Organization (HMO) 0 Total Births 0 Inpatient Days Inpatient Days 423 0 Newborn Days 0 Preferred Provider Yes Organization (PPO)

# 338 ThedaCare Medical Center Orthopedics, Spine and Pain

Appleton, WI 54911

	Level of	Beds Set Up & Staffed	Discharges &	Patient Days	Occupancy	Average Census	Average Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	3	0	0	0	0.0%	0.0	0.0
Orthopedic	1	12	300	423	9.7%	1.2	1.4
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	3	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	3	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	3	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0
Burn Care	3	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	4	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	4	0	4.0	Surgical Personnel		9	1	9.1
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		7	2	7.6
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		0	0	0.0
Dental Hygienists	0	0	0.0	Occupational Therapists		1	1	1.5
Registered Nurses	36	16	44.2	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		15	3	16.2
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		2	0	2.0
Ancillary Nursing Personnel	1	0	1.0	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		16	12	20.2
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		27	7	29.6
Pharmacy Personnel	2	0	2.0					
Clinical Laboratory Personnel	8	3	8.3		Total	128	45	145.7

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

338 ThedaCare Medical Center Orthopedics, Spine and Pain

Appleton, WI 54911			All GMS Hos	spitals	Analysis Are	ea	Volume G	Group	FY 2023	S vs.
Selected Financial Statistics		FY 2023	Value	Ratio	3 Value	Ratio	2 Value	Ratio	FY	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$80,626,265	44.5%	48.2%	0.92	49.9%	0.89	47.8%	0.93	0.0%	N/A
Medical Assistance	\$14,790,008	8.2%	14.2%	0.57	11.2%	0.73	12.9%	0.63	0.0%	N/A
Commercial	\$84,022,159	46.4%	32.4%	1.43	35.7%	1.30	35.2%	1.32	0.0%	N/
All Other	\$1,813,535	1.0%	5.2%	0.19	3.1%	0.32	4.2%	0.24	0.0%	N/
Deductions as % of Total Gro										
Medicare	\$53,578,794	29.6%	37.1%	0.80	36.8%	0.80	28.9%	1.02	0.0%	N/
Medical Assistance	\$13,392,669	7.4%	11.2%	0.66	8.8%	0.84	8.0%	0.92	0.0%	N/
Commercial	\$33,023,018	18.2%	14.9%	1.22	16.3%	1.12	13.7%	1.33	0.0%	N/
Charity Care	\$478,843	0.3%	0.7%	0.36	0.8%	0.34	0.6%	0.47	0.0%	N/
Bad Debt	\$151,171	0.1%	0.8%	0.10	0.7%	0.11	0.8%	0.10	0.0%	N/
All Other	\$712,769	0.4%	3.1%	0.13	1.8%	0.22	5.2%	0.08	0.0%	N/
Total Deductions	\$101,337,264	55.9%	67.9%	0.82	65.2%	0.86	57.3%	0.98	0.0%	N.
Other Revenue & Net Gains o		99.9.7.								
Other Revenue as % of Tota		0.7%	6.4%	0.11	2.4%	0.30	2.9%	0.24	0.0%	N
Net Gains/Losses as % of N		0.0%	11.1%	N/A	16.2%	N/A	7.9%	N/A	0.0%	N/
Expenses as % of Total Exper						: : : : : :				
Salary/Fringe Benefits	\$18,735,027	26.6%	41.6%	0.64	38.2%	0.70	41.9%	0.64	0.0%	N
Supplies & Services	\$43,493,268;	61.8%	52.7%	1.17	56.2%	1.10	51.7%	1.20	0.0%	N.
Capital Component	\$8,127,010	11.6%	5.7%	2.01	5.6%	2.05	6.4%	1.80	0.0%	N
Fiscal Statistics	φο, 127,010,	11.070	J. 1. /0	4.0!	3.0 /0	2.00	0.470	1.00	0.070	! Ŋ
		12.6%	6.4%	1.09	11.1%	1.13	12.9%	0.98	0.0%	N
Operating Margin (%)	/ )			1.98	13.0%	0.97				
Total Hospital Net Income (%	<sup>70</sup> )	12.6%	7.1%	1.77	9.2%	1.84	13.9%	0.91	0.0%	N,
Return on Equity (%)		17.0%	3.1%	5.56			1.2%	14.52	0.0%	N.
Current Ratio	a Dagairrabla	7.0	2.9	2.44	27.3	0.26	1.0	7.06	0.0	N
Days in Net Patient Accounts	s Receivable	45.3	85.9	0.53	50.2	0.90	442.3	0.10	0.0	N.
Average Payment Period		8.1	125.5	0.06	13.9	0.58	1183.6	0.01	0.0	N.
Equity Financing (%)		97.6%	57.8%	1.69	94.3%	1.04	33.2%	2.94	0.0%	N
Long-Term Debt to Equity Ra	atio	0.0	0.4	N/A	0.0	N/A	1.2	N/A	0.0	N
Times Interest Earned		0.0	12.0	N/A	761.1	N/A	46.5	N/A	0.0	N
Total Asset Turnover		1.4	0.4	3.16	0.7	1.94	0.1	16.15	0.0	N
Average Age of Plant (Years		6.7	19.6	0.34	8.8	0.76	99.6	0.07	0.0	N
Increase (Decrease) Total N		0.0%	3.9%	N/A	5.6%	N/A	20.1%	N/A	0.0%	N
Outpatient Gross Revenue (	% of Total GPR)	88.3%	67.6%	1.31	71.7%	1.23	85.5%	1.03	N/A	N
Net Revenue Statistics										
Inpatient Net Revenue per D		\$26,456	\$19,469	1.36	\$13,116	2.02	\$16,973	1.56	\$0	N.
Inpatient Net Revenue per D		\$21,794	\$3,859	5.65	\$3,156	6.91	\$3,576	6.09	\$0	N.
Outpatient Net Revenue per	· Visit	\$2,678	\$875	3.06	\$911	2.94	\$948	2.83	\$0	N/
Income State	ement		As	sets			Liabil	ities & Fun	d Balances	
ross Patient Revenue (GPR)	\$181,251,967	Cash & Ca	sh Equivalents		\$0	Curre	nt Liabilities		\$1	,414,36
ess Deductions	\$101,337,264		Receivables		\$9,927,778		-Term Debt			
Net Patient Revenue	\$79,914,703	Other Rece			\$0		Liabilities			9
lus Other Revenue	\$580,518				**		ototal		\$1	,414,36
Total Revenue	\$80,495,220	Land. Build	lings & Equipmer	nt (Net)	\$49,688,621				Ψ.	, .,
ess Expenses	\$70,355,305	Other Asse		\··-•/	\$0	Unre	stricted Fund Ba	alance	\$58	3,202,04
lon-Operating Gains/Losses	\$0				ΨΟ		icted Fund Bala		φου	,,202,01 \$
Net Income	\$10,139,915	Total Asset	s		\$59,616,399		Liabilities & Fur		\$50	,616,40
110t moonic	ψ10,103,913	1010173301	.5		Ψ00,010,099	iotai		ia Dalailo	φυσ	,,,,, <del>,</del> ,,

003 ThedaCare Regional Medical Center - Appleton, Inc.

1818 North Meade Street Appleton, WI 54911

920-731-4101

Fiscal Year: 01/01 to 12/31

Control:

Type: GMS

General Medical & Surgical

Other Not-For-Profit

County: Outagamie

Analysis Area: Lake Winnebago (3)

Volume Group: 7

		All GMS Ho	spitals	Analysis Area 3		Volume G 7	roup	FY 2023 vs. 2022	
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	74.4%	61.5%	1.21	60.2%	1.24	75.8%	0.98	56.2%	1.32
Obstetrics	20.1%	41.1%	0.49	34.1%	0.14	51.5%	0.39	20.7%	0.98
Pediatrics	0.0%	67.0%	N/A	39.5%	N/A	55.6%	N/A	0.0%	N/A
Total Hospital	59.2%	61.6%	0.96	57.4%	1.03	70.4%	0.84	48.8%	1.21
Average Census (Patients)									
Adult Medical-Surgical	67.0	24.9	2.69	23.5	2.86	100.5	0.67	62.4	1.07
Obstetrics	4.6	5.0	0.92	4.7	0.98	13.4	0.35	4.8	0.98
Pediatrics	0.0	1.7	N/A	0.5	N/A	4.8	N/A	0.0	N/A
Total Hospital	79.9	44.9	1.78	34.4	2.32	190.9	0.42	76.2	1.05
Average Length of Stay (Days)									
Adult Medical-Surgical	3.7	4.5	0.82	4.0	0.92	4.8	0.77	4.0	0.93
Obstetrics	2.1	2.4	0.88	2.4	0.91	2.5	0.86	2.1	1.03
Pediatrics	0.0	3.8	N/A	3.3	N/A	4.2	N/A	0.0	N/A
Total Hospital	3.7	4.9	0.77	4.2	0.89	5.2	0.72	4.0	0.94
Surgical Operations									
Inpatient	2,895	989	2.93	966	3.00	3,644	0.79	2,701	1.07
Outpatient	20,541	4,208	4.88	5,983	3.43	11,922	1.72	19,663	1.04
Inpatient as % of All Surgeries	12.4%	19.0%	0.65	13.9%	0.89	23.4%	0.53	12.1%	1.02
Outpatient Visits									
Non-Emergency Visits	156,139	131,799	1.18	87,094	1.79	419,931	0.37	157,923	0.99
Emergency Visits	34,127	16,822	2.03	15,140	2.25	42,605	0.80	32,639	1.05
Full-Time Equivalents (FTEs)									
Administrators	32.0	17.5	1.83	11.2	2.85	59.1	0.54	37.0	0.86
Nurses, Licensed	334.4	232.9	1.44	165.8	2.02	886.0	0.38	362.9	0.92
Ancillary Nursing Personnel	6.7	42.6	0.16	14.8	0.45	175.9	0.04	14.4	0.47
All Other Personnel	523.0	453.0	1.15	252.7	2.07	1,728.4	0.30	566.9	0.92
Total FTEs	896.1	746.0	1.20	444.5	2.02	2,849.5	0.31	981.2	0.91
FTEs per 100 Patient Census (Adjusted)									
Administrators	12.3	12.3	1.00	9.5	1.30	11.2	1.10	14.3	0.86
Nurses, Licensed	128.8	163.8	0.79	140.0	0.92	167.8	0.77	140.1	0.92
Ancillary Nursing Personnel	2.6	30.0	0.09	12.5	0.21	33.3	0.08	5.6	0.46
All Other Personnel	201.4	318.6	0.63	213.4	0.94	327.4	0.62	218.8	0.92
Total FTEs	345.1	524.6	0.66	375.4	0.92	539.8	0.64	378.7	0.91

Total Hospital:

Beds Set Up & Staffed 135

Discharges 7,830
Inpatient Days 29,154

Contract with:

Health Maintenance
Organization (HMO)

Preferred Provider
Organization (PPO)

Yes Yes Medicare-certified Swing Beds:Newborn Nursery:Average Beds Used0Bassinets18Discharges0Total Births777Inpatient Days0Newborn Days1,412

# 003 ThedaCare Regional Medical Center - Appleton, Inc.

Appleton, WI 54911

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care ´	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	90	6,561	24,456	74.4%	67.0	3.7
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	2	0	144	218	0.0%	0.6	1.5
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	23	790	1,691	20.1%	4.6	2.1
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	2	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	2	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	22	285	2,789	34.7%	7.6	9.8
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	4	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	3	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0_	0_	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	32	0	32.0	Surgical Personnel		23	9	25.8
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		64	12	69.7
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		18	5	19.4
Dental Hygienists	0	0	0.0	Occupational Therapists		2	5	4.8
Registered Nurses	251	155	317.4	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		10	1	10.1
Licensed Practical Nurses	12	11	17.0	Physical Therapy Assistants/Aides		0	1	0.5
Ancillary Nursing Personnel	2	22	6.7	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		9	7	12.4
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		7	0	7.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		122	51	138.4
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		156	49	176.4
Pharmacy Personnel	28	9	31.5					
Clinical Laboratory Personnel	22	4	24.4		Total	760	342	896.1

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

## 003 ThedaCare Regional Medical Center - Appleton, Inc.

Appleton, WI 54911	an Comon 7 Approxim, mo	•	All GMS Ho	spitals	Analysis Are	ea	Volume G	roup	FY 2023 vs	3. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	3 Value	Ratio	7 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$501,827,302	51.1%	48.2%	1.06	49.9%	1.02	48.7%	1.05	51.3%	1.00
Medical Assistance	\$78,692,233	8.0%	14.2%	0.56	11.2%	0.71	13.0%	0.62	7.7%	1.04
Commercial	\$382,307,156	38.9%	32.4%	1.20	35.7%	1.09	32.4%	1.20	39.4%	0.99
All Other	\$19,582,944	2.0%	5.2%	0.38	3.1%	0.63	5.9%	0.34	1.6%	1.25
Deductions as % of Total Gro										
Medicare	\$362,775,600	36.9%	37.1%	1.00	36.8%	1.00	38.0%	0.97	36.8%	1.00
Medical Assistance	\$61,958,292	6.3%	11.2%	0.56	8.8%	0.72	10.4%	0.60	6.2%	1.02
Commercial	\$189,289,477	19.3%	14.9%	1.29	16.3%	1.18	15.8%	1.22	17.2%	1.12
Charity Care	\$6,781,953	0.7%	0.7%	0.95	0.8%	0.89	0.8%	0.86	0.6%	1.07
Bad Debt	\$7,083,770	0.7%	0.8%	0.85	0.7%	0.97	0.8%	0.93	1.0%	0.75
All Other	\$9,695,987	1.0%	3.1%	0.32	1.8%	0.55	3.4%	0.29	0.7%	1.42
Total Deductions	\$637,585,079	64.9%	67.9%	0.96	65.2%	1.00	69.2%	0.94	62.5%	1.04
Other Revenue & Net Gains of					00.270	!				! : • ! .
Other Revenue as % of Total		0.9%	6.4%	0.14	2.4%	0.37	7.4%	0.12	2.5%	0.36
Net Gains/Losses as % of N		0.1%	11.1%	0.01	16.2%	0.01	7.6%	0.12	0.0%	12.80
Expenses as % of Total Expe					10.270		1			12.00
Salary/Fringe Benefits	\$102,855,402	34.3%	41.6%	0.83	38.2%	0.90	40.0%	0.86	33.6%	1.02
Supplies & Services	\$180,317,541	60.2%	52.7%	1.14	56.2%	1.07	54.9%	1.10	60.8%	0.99
Capital Component	\$16,401,998	5.5%	5.7%	0.95	5.6%	0.97	5.1%	1.08	5.7%	0.97
Fiscal Statistics	φ10,401,990.			0.35	3.0.70	0.31	]	!		0.31
Operating Margin (%)		13.9%	6.4%	2.18	11.1%	1.25	5.8%	2.39	11.8%	1.18
Total Hospital Net Income (	26)	13.9%	7.1%	1.96	13.0%	1.23	6.3%	2.22	11.8%	1.18
Return on Equity (%)	76)	14.2%	3.1%	4.66	9.2%	1.54	4.7%	3.06	11.7%	1.10
Current Ratio		37.9	2.9	13.19	27.3	1.39	5.7	6.67	31.6	1.21
Days in Net Patient Account	to Bossiyabla	45.3	85.9	0.53	50.2	0.90	57.7	0.07	55.0	0.82
	is Neceivable	43.3 7.7	125.5	0.06	13.9	0.55	46.2	0.79	6.9	1.12
Average Payment Period		98.1%	57.8%	1.70	94.3%	1.04	72.7%			
Equity Financing (%)								1.35	98.3%	1.00
Long-Term Debt to Equity R	auo	0.0	0.4	0.00	0.0	5.14	0.2	0.01	0.0	0.99
Times Interest Earned		0.0	12.0	N/A	761.1	N/A	12.2	N/A	0.0	N/A
Total Asset Turnover	- \	1.0	0.4	2.40	0.7	1.47	0.7	1.39	1.0	1.03
Average Age of Plant (Years		6.7	19.6	0.34	8.8	0.76	13.4	0.50	8.3	0.80
Increase (Decrease) Total N		6.0%	3.9%	1.52	5.6%	1.07	3.5%	1.72	-4.3%	N/A
Outpatient Gross Revenue	(% of lotal GPR)	69.8%	67.6%	1.03	71.7%	0.97	62.1%	1.12	70.8%	0.99
Net Revenue Statistics	S: 1	<b>#</b> 40 <b>F</b> 04	<b>#40.400</b>	0.04	<b>640.440</b>	0.00	000 450	0.57	<b>#40.00</b> 5	0.00
Inpatient Net Revenue per I		\$12,531	\$19,469	0.64	\$13,116	0.96	\$22,156	0.57	\$12,825	0.98
Inpatient Net Revenue per I		\$3,424	\$3,859	0.89	\$3,156	1.08	\$4,083	0.84	\$3,266	1.05
Outpatient Net Revenue pe		\$1,334	\$875	1.52	\$911	1.46	\$987	1.35	\$1,278	1.04
Income Stat				sets				ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$982,409,636		sh Equivalents		\$178,626,110		ent Liabilities			5,022,390
Less Deductions	\$637,585,079		t Receivables		\$42,837,448		-Term Debt		;	\$366,528
Net Patient Revenue	\$344,824,557	Other Rece	eivables		\$0		r Liabilities			\$0
Plus Other Revenue	\$3,114,661					Sub	ototal		\$6	5,388,918
Total Revenue	\$347,939,218	Land, Build	lings & Equipmer	nt (Net)	\$109,727,136	:				
Less Expenses	\$299,574,941	Other Asse	ets		\$8,682,375		stricted Fund Ba		\$333	3,484,151
Non-Operating Gains/Losses	\$46,149	:					icted Fund Bala			\$0
Net Income	\$48,410,426	Total Asset	S		\$339,873,069	Total	Liabilities & Fun	d Balance	\$339	9,873,069

## 006 Tamarack Health Ashland Medical Center

1615 Maple Lane Ashland, WI 54806

Fiscal Year: Type:

10/01 to 09/30 GMS

Critical Access Hospital

Other Not-For-Profit

County: Analysis Area: Wolume Group: 6

Ashland Western Lake Superior (7)

> 8 203 376

715-685-5500 Control:

		All GMS Ho	spitals	Analysis .	Area	Volume G	roup	FY 2023 vs.	. 2022
				7		6			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	94.1%	61.5%	1.53	31.6%	2.98	62.5%	1.51	84.1%	1.12
Obstetrics	27.4%	41.1%	0.67	23.2%	0.06	35.5%	0.77	27.6%	0.99
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	90.3%	N/A	0.0%	N/A
Total Hospital	81.3%	61.6%	1.32	33.6%	2.42	61.3%	1.33	74.6%	1.09
Average Census (Patients)									
Adult Medical-Surgical	18.8	24.9	0.75	6.2	3.02	27.9	0.67	16.8	1.12
Obstetrics	1.4	5.0	0.27	1.0	1.31	4.2	0.33	1.4	0.99
Pediatrics	0.0	1.7	N/A	0.0	N/A	3.6	N/A	0.0	N/A
Total Hospital	28.4	44.9	0.63	7.7	3.68	54.3	0.52	26.1	1.09
Average Length of Stay (Days)									
Adult Medical-Surgical	4.8	4.5	1.05	4.5	1.07	4.4	1.08	4.0	1.21
Obstetrics	2.3	2.4	0.93	2.2	1.01	2.4	0.94	2.3	0.99
Pediatrics	0.0	3.8	N/A	0.0	N/A	3.4	N/A	0.0	N/A
Total Hospital	5.4	4.9	1.11	4.7	1.14	4.7	1.14	4.6	1.17
Surgical Operations									
Inpatient	194	989	0.20	53	3.67	1,120	0.17	223	0.87
Outpatient	2,326	4,208	0.55	1,137	2.05	5,321	0.44	2,204	1.06
Inpatient as % of All Surgeries	7.7%	19.0%	0.40	4.4%	1.73	17.4%	0.44	9.2%	0.84
Outpatient Visits									
Non-Emergency Visits	81,333	131,799	0.62	38,279	2.12	201,183	0.40	79,606	1.02
Emergency Visits	10,825	16,822	0.64	7,241	1.49	23,507	0.46	10,346	1.05
Full-Time Equivalents (FTEs)									
Administrators	4.0	17.5	0.23	2.3	1.71	18.1	0.22	4.0	1.00
Nurses, Licensed	124.3	232.9	0.53	73.5	1.69	312.2	0.40	141.1	0.88
Ancillary Nursing Personnel	26.9	42.6	0.63	11.3	2.38	44.9	0.60	23.8	1.13
All Other Personnel	373.8	453.0	0.83	164.2	2.28	592.5	0.63	366.9	1.02
Total FTEs	529.1	746.0	0.71	251.4	2.10	967.7	0.55	535.9	0.99
FTEs per 100 Patient Census (Adjusted)									
Administrators	2.1	12.3	0.17	3.5	0.61	9.7	0.22	2.6	0.82
Nurses, Licensed	66.8	163.8	0.41	111.2	0.60	167.7	0.40	92.6	0.72
Ancillary Nursing Personnel	14.5	30.0	0.48	17.1	0.85	24.1	0.60	15.6	0.93
All Other Personnel	200.8	318.6	0.63	248.5	0.81	318.3	0.63	240.8	0.83
Total FTEs	284.2	524.6	0.54	380.3	0.75	519.9	0.55	351.7	0.81
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	Nursery:	

Total Hospital:		Contract with:		Medicare-certified Swing Beds:		Newborn Nursery:
Beds Set Up & Staffed	35	Health Maintenance		Average Beds Used	0	Bassinets
Discharges	1,929	Organization (HMO)	No	Discharges	0	Total Births
Inpatient Days	10,382	Preferred Provider Organization (PPO)	No	Inpatient Days	0	Newborn Days

#### 006 Tamarack Health Ashland Medical Center

Ashland, WI 54806

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	09/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	20	1,433	6,869	94.1%	18.8	4.8
Orthopedic	5	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	5	0	0	0	0.0%	0.0	0.0
Hospice	5	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	5	0	0	0	0.0%	0.0	0.0
Obstetrics	1	5	221	500	27.4%	1.4	2.3
Psychiatric	1	10	496	3,013	82.5%	8.3	6.1
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	5	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	4	0	4.0	Surgical Personnel	8	3	8.6
Physicians & Dentists	20	0	20.0	Radiological Services Personnel	15	1	15.2
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	8	2	8.4
Dental Hygienists	0	0	0.0	Occupational Therapists	4	1	4.2
Registered Nurses	89	35	102.3	Occupational Therapy Assistants/Aides	3	0	3.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists	6	1	6.6
Licensed Practical Nurses	1	3	3.2	Physical Therapy Assistants/Aides	3	1	3.5
Ancillary Nursing Personnel	26	4	26.9	Recreational Therapists	0	0	0.0
Physician Assistants	5	1	5.2	Dietitians & Nutritionists	2	0	2.0
Nurse Practitioners	11	1	11.2	Psychologists	2	0	2.0
Certified Registered Nurse Anesthetists	7	1	7.7	Social Workers	5	1	5.8
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals	81	0	81.0
Health Info Mgmt-Administrators/Technicians	4	2	5.0	All Other Personnel	146	65	172.9
Pharmacy Personnel	6	2	7.2				
Clinical Laboratory Personnel	9	3	9.6	Т	otal 478	130	529.1

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 006 Tamarack Health Ashland Medical Center

Ashland, WI 54806			All GMS Hos	spitals	Analysis Are	ea	Volume Gr	oup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	7 Value	Ratio	6 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$164,378,671	55.1%	48.2%	1.14	52.4%	1.05	44.9%	1.23	51.9%	1.06
Medical Assistance	\$45,321,542	15.2%	14.2%	1.07	16.1%	0.94	18.0%	0.84	16.6%	0.91
Commercial	\$69,948,667	23.4%	32.4%	0.72	25.8%	0.91	32.5%	0.72	26.2%	0.89
All Other	\$18,835,399	6.3%	5.2%	1.21	5.6%	1.13	4.6%	1.39	5.3%	1.20
Deductions as % of Total Gros	ss Patient Revenue									
Medicare	\$93,543,877	31.3%	37.1%	0.85	28.7%	1.09	35.8%	0.88	28.3%	1.11
Medical Assistance	\$30,198,295	10.1%	11.2%	0.90	11.1%	0.91	14.0%	0.72	10.4%	0.97
Commercial	\$11,121,497	3.7%	14.9%	0.25	5.9%	0.63	13.9%	0.27	4.4%	0.84
Charity Care	\$947,020	0.3%	0.7%	0.43	0.4%	0.79	0.5%	0.59	0.3%	1.09
Bad Debt	\$2,888,819	1.0%	0.8%	1.14	1.5%	0.65	0.8%	1.17	1.4%	0.70
All Other	\$11,157,568	3.7%	3.1%	1.19	2.7%	1.40	2.9%	1.30	3.3%	1.12
Total Deductions	\$149,857,077	50.2%	67.9%	0.74	50.3%	1.00	67.9%	0.74	48.2%	1.04
Other Revenue & Net Gains or										
Other Revenue as % of Tota		1.1%	6.4%	0.17	1.5%	0.71	6.1%	0.18	1.0%	1.08
Net Gains/Losses as % of N	et Income	53.0%	11.1%	4.79	27.6%	1.92	10.0%	5.31	N/A	N/A
Expenses as % of Total Expen	ises									
Salary/Fringe Benefits	\$64,258,289	45.8%	41.6%	1.10	49.7%	0.92	43.9%	1.04	46.7%	0.98
Supplies & Services	\$65,449,183	46.7%	52.7%	0.89	43.4%	1.08	49.1%	0.95	45.0%	1.04
Capital Component	\$10,492,052	7.5%	5.7%	1.30	6.9%	1.09	6.9%	1.08	8.4%	0.90
Fiscal Statistics										
Operating Margin (%)		6.7%	6.4%	1.05	9.6%	0.70	7.1%	0.94	9.1%	0.74
Total Hospital Net Income (%	6)	13.2%	7.1%	1.86	12.8%	1.04	7.8%	1.69	3.1%	4.28
Return on Equity (%)	,	8.7%	3.1%	2.83	1.6%	5.43	2.1%	4.12	1.8%	4.72
Current Ratio		9.9	2.9	3.43	1.3	7.34	2.2	4.47	10.4	0.95
Days in Net Patient Accounts	s Receivable	49.8	85.9	0.58	276.9	0.18	119.9	0.42	50.1	0.99
Average Payment Period		42.5	125.5	0.34	717.7	0.06	229.7	0.19	33.0	1.29
Equity Financing (%)		79.9%	57.8%	1.38	40.6%	1.97	53.3%	1.50	79.5%	1.00
Long-Term Debt to Equity Ra	atio	0.1	0.4	0.37	0.9	0.17	0.5	0.29	0.2	0.86
Times Interest Earned		30.8	12.0	2.56	29.2	1.06	9.1	3.40	6.1	5.09
Total Asset Turnover		0.6	0.4	1.42	0.1	5.04	0.3	2.28	0.6	0.96
Average Age of Plant (Years	)	6.5	19.6	0.33	54.5	0.12	25.3	0.26	6.1	1.06
Increase (Decrease) Total No	et Patient Revenue	7.4%	3.9%	1.87	7.7%	0.95	4.1%	1.80	13.0%	0.57
Outpatient Gross Revenue (	% of Total GPR)	86.0%	67.6%	1.27	88.6%	0.97	71.5%	1.20	83.7%	1.03
Net Revenue Statistics										
Inpatient Net Revenue per D	ischarge	\$15,668	\$19,469	0.80	\$17,278	0.91	\$18,306	0.86	\$16,225	0.97
Inpatient Net Revenue per D	ay	\$3,170	\$3,859	0.82	\$3,301	0.96	\$3,976	0.80	\$3,710	0.85
Outpatient Net Revenue per	Visit	\$1,316	\$875	1.50	\$1,111	1.18	\$752	1.75	\$1,207	1.09
Income State	ement		As	sets		:	Liabili	ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$298,484,278	Cash & Ca	sh Equivalents		\$123,948,930	Curre	nt Liabilities		\$15	5,233,706
Less Deductions	\$149,857,077		Receivables		\$20,289,401	Long-	Term Debt			3,410,101
Net Patient Revenue	\$148,627,201	Other Rece			\$940,511		Liabilities			,170,283
Plus Other Revenue	\$1,628,428	:			, ,		total			,814,090
Total Revenue	\$150,255,629	Land, Build	lings & Equipmer	nt (Net)	\$90,370,336	:				
Less Expenses	\$140,199,524	Other Asse		` '	\$11,780,376	Unres	stricted Fund Ba	lance	\$197	,515,464
Non-Operating Gains/Losses	\$11,345,012				. , ,		icted Fund Balaı			\$0
Net Income	\$21,401,117	Total Asset	S		\$247,329,554		Liabilities & Fun		\$247	,329,554
	, = ., ,				, , ,				Ţ <b>_</b>	, -,

## 007 Western Wisconsin Health

1100 Bergslien St Baldwin, WI 54002 715-684-3311

Fiscal Year: Type:

10/01 to 09/30 GMS

County: Analysis Area: Critical Access Hospital

Saint Croix West Central (5A)

Volume Group:

Control	
COLLIG	

Other Not-For-Profit

/15-084-3311		Contr	oi. O	ther Not-For-Pro	JIIL				
		All GMS Ho	ospitals	Analysis 5A	Area	Volume G 4	roup	FY 2023 v	s. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	137.9%	61.5%	2.24	56.8%	2.43	42.9%	3.22	64.8%	2.13
Obstetrics	68.2%	41.1%	1.66	34.7%	0.04	20.5%	3.32	126.3%	0.54
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	114.7%	61.6%	1.86	54.3%	2.11	39.2%	2.92	71.6%	1.60
Average Census (Patients)									
Adult Medical-Surgical	5.5	24.9	0.22	12.6	0.44	9.2	0.60	5.2	1.07
Obstetrics	1.4	5.0	0.27	2.6	0.52	1.1	1.23	1.3	1.08
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	6.9	44.9	0.15	18.5	0.37	12.6	0.55	6.4	1.07
Average Length of Stay (Days)									
Adult Medical-Surgical	3.7	4.5	0.82	4.3	0.86	3.7	0.99	4.6	0.82
Obstetrics	1.6	2.4	0.67	2.3	0.71	2.0	0.79	2.0	0.82
Pediatrics	0.0	3.8	N/A	0.0	N/A	2.0	N/A	0.0	N/A
Total Hospital	3.8	4.9	0.78	4.4	0.86	3.8	1.00	3.6	1.04
Surgical Operations									
Inpatient	116	989	0.12	358	0.32	224	0.52	94	1.23
Outpatient	729	4,208	0.17	2,715	0.27	2,033	0.36	644	1.13
Inpatient as % of All Surgeries	13.7%	19.0%	0.72	11.6%	1.18	9.9%	1.39	12.7%	1.08
Outpatient Visits									
Non-Emergency Visits	110,541	131,799	0.84	80,185	1.38	77,115	1.43	78,847	1.40
Emergency Visits	4,926	16,822	0.29	8,854	0.56	11,550	0.43	4,642	1.06
Full-Time Equivalents (FTEs)									
Administrators ` ´	15.0	17.5	0.86	10.4	1.44	10.6	1.42	15.0	1.00
Nurses, Licensed	76.3	232.9	0.33	132.4	0.58	97.4	0.78	70.3	1.09
Ancillary Nursing Personnel	8.8	42.6	0.21	20.9	0.42	15.0	0.59	15.8	0.56
All Other Personnel	203.9	453.0	0.45	273.9	0.74	210.0	0.97	194.2	1.05
Total FTEs	304.0	746.0	0.41	437.6	0.69	333.0	0.91	295.2	1.03
FTEs per 100 Patient Census (Adjusted)									
Administrators	31.0	12.3	2.52	13.2	2.35	15.0	2.06	32.4	0.95
Nurses, Licensed	157.6	163.8	0.96	167.9	0.94	138.1	1.14	152.0	1.04
Ancillary Nursing Personnel	18.2	30.0	0.61	26.5	0.69	21.2	0.86	34.1	0.53
All Other Personnel	421.0	318.6	1.32	347.5	1.21	297.9	1.41	420.0	1.00
Total FTEs	627.8	524.6	1.20	555.1	1.13	472.2	1.33	638.5	0.98
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:	Newborn Nursery:			
Beds Set Up & Staffed 6	Health Maintenance			verage Beds Us				Bassinets 1	
D: 1 005		o. Yes		. , 5			T ( )		000

Discharges 665 Inpatient Days 2,512

Organization (HMO) Preferred Provider Organization (PPO)

Yes No

Discharges 38 Inpatient Days 360

Total Births Newborn Days

303 489

# 007 Western Wisconsin Health

Baldwin, WI 54002

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	09/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	2	4	542	2,014	137.9%	5.5	3.7
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	2	309	498	68.2%	1.4	1.6
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	5	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	15	0	15.0	Surgical Personnel		3	3	5.2
Physicians & Dentists	13	0	17.9	Radiological Services Personnel		6	3	7.3
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		2	1	2.0
Dental Hygienists	0	0	0.0	Occupational Therapists		1	1	1.8
Registered Nurses	25	72	62.2	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	3	1	3.8	Physical Therapists		3	2	4.5
Licensed Practical Nurses	0	1	0.1	Physical Therapy Assistants/Aides		1	0	1.0
Ancillary Nursing Personnel	2	15	8.8	Recreational Therapists		0	0	0.0
Physician Assistants	1	0	1.0	Dietitians & Nutritionists		2	2	2.2
Nurse Practitioners	8	3	10.2	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		5	0	5.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		7	7	8.2
Health Info Mgmt-Administrators/Technicians	11	0	11.0	All Other Personnel		62	51	81.9
Pharmacy Personnel	2	7	7.0					
Clinical Laboratory Personnel	7	6	10.3		Total	209	190	304.0

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 007 Western Wisconsin Health

Baldwin, WI 54002			All GMS Ho	spitals	Analysis Ar	ea	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	5A Value	Ratio	4 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$37,986,723	35.3%	48.2%	0.73	51.7%	0.68	47.9%	0.74	37.8%	0.93
Medical Assistance	\$22,785,682	21.2%	14.2%	1.49	12.2%	1.74	13.8%	1.53	18.4%	1.15
Commercial	\$44,732,027	41.6%	32.4%	1.28	31.5%	1.32	33.5%	1.24	41.5%	1.00
All Other	\$2,147,392	2.0%	5.2%	0.38	4.7%	0.43	4.8%	0.42	2.3%	0.86
Deductions as % of Total Gros	s Patient Revenue									
Medicare	\$16,557,702	15.4%	37.1%	0.41	34.8%	0.44	33.7%	0.46	12.0%	1.29
Medical Assistance	\$5,952,847	5.5%	11.2%	0.49	8.8%	0.62	10.5%	0.53	9.9%	0.56
Commercial	\$18,258,619	17.0%	14.9%	1.14	10.5%	1.62	14.1%	1.20	13.3%	1.28
Charity Care	\$304,949	0.3%	0.7%	0.39	0.4%	0.75	0.6%	0.46	0.9%	0.30
Bad Debt	\$1,910,524	1.8%	0.8%	2.09	1.1%	1.55	1.0%	1.72	0.6%	2.91
All Other	\$3,349	0.0%	3.1%	0.00	3.0%	0.00	2.9%	0.00	-0.2%	N/A
Total Deductions	\$42,987,990	39.9%	67.9%	0.59	58.7%	0.68	62.8%	0.64	36.5%	1.09
Other Revenue & Net Gains or	Losses									
Other Revenue as % of Total	l Revenue	5.9%	6.4%	0.93	4.2%	1.42	6.2%	0.95	9.2%	0.65
Net Gains/Losses as % of Ne	et Income	39.5%	11.1%	3.57	33.8%	1.17	28.7%	1.38	N/A	N/A
Expenses as % of Total Expen	ses									
Salary/Fringe Benefits	\$37,190,538	57.3%	41.6%	1.38	48.8%	1.17	47.2%	1.21	58.6%	0.98
Supplies & Services	\$23,888,208	36.8%	52.7%	0.70	46.5%	0.79	46.1%	0.80	35.3%	1.04
Capital Component	\$3,856,076	5.9%	5.7%	1.03	4.7%	1.27	6.7%	0.89	6.1%	0.98
Fiscal Statistics										
Operating Margin (%)		5.6%	6.4%	0.87	4.9%	1.14	6.7%	0.83	5.1%	1.09
Total Hospital Net Income (%	<b>(a)</b>	8.9%	7.1%	1.25	7.2%	1.23	9.1%	0.97	4.4%	2.01
Return on Equity (%)		7.9%	3.1%	2.60	1.3%	6.09	4.6%	1.73	4.1%	1.93
Current Ratio		4.4	2.9	1.52	1.1	3.87	14.3	0.31	4.6	0.95
Days in Net Patient Accounts	Receivable	52.2	85.9	0.61	210.1	0.25	49.3	1.06	43.5	1.20
Average Payment Period		43.1	125.5	0.34	460.7	0.09	35.0	1.23	32.3	1.34
Equity Financing (%)		52.3%	57.8%	0.91	38.6%	1.36	57.4%	0.91	49.0%	1.07
Long-Term Debt to Equity Ra	atio	0.7	0.4	1.74	0.9	0.74	0.1	5.33	0.8	0.81
Times Interest Earned		9.7	12.0	0.80	22.9	0.42	16.7	0.58	4.8	2.02
Total Asset Turnover		0.9	0.4	2.02	0.2	4.88	0.5	1.76	0.9	0.92
Average Age of Plant (Years)		8.0	19.6	0.41	56.0	0.14	11.3	0.71	7.4	1.08
Increase (Decrease) Total No	et Patient Revenue	14.8%	3.9%	3.76	7.4%	2.00	3.0%	4.98	28.7%	0.52
Outpatient Gross Revenue (	% of Total GPR)	88.5%	67.6%	1.31	76.6%	1.15	82.2%	1.08	86.3%	1.02
Net Revenue Statistics										
Inpatient Net Revenue per D	ischarge	\$11,143	\$19,469	0.57	\$17,024	0.65	\$12,086	0.92	\$12,606	0.88
Inpatient Net Revenue per D	ay	\$3,153	\$3,859	0.82	\$3,633	0.87	\$3,093	1.02	\$3,203	0.98
Outpatient Net Revenue per	Visit	\$510	\$875	0.58	\$979	0.52	\$740	0.69	\$645	0.79
Income State	ement	:	As	sets			Liabili	ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$107,651,821	Cash & Cas	sh Equivalents		\$14,214,956	Curre	nt Liabilities		\$7	7,322,560
Less Deductions	\$42,987,990	Net Patient	Receivables		\$9,246,940	Long-	Term Debt		\$28	3,363,800
Net Patient Revenue	\$64,663,831	Other Rece	eivables		\$1,844,102		Liabilities			2,190,324
Plus Other Revenue	\$4,090,533				•		ototal			7,876,684
Total Revenue	\$68,754,362	Land, Build	lings & Equipmer	nt (Net)	\$32,949,511					
Less Expenses	\$64,934,822	Other Asse		• •	\$21,221,290	Unres	stricted Fund Ba	lance	\$41	1,600,113
LOGO EXPONEGO										
Non-Operating Gains/Losses	\$2,496,856					Restr	icted Fund Bala	nce		\$0

#### 008 SSM Health St. Clare Hospital - Baraboo

707 Fourteenth Street Baraboo, WI 53913 608-356-1400

Fiscal Year: 01/01 to 12/31

Type: GMS

Control:

General Medical & Surgical Religious Organization

County: Sauk Analysis Area:

Southern (1)

Volume Group:

		All GMS Ho	ospitals	Analysis	Area	Volume G	roup	FY 2023 vs	. 2022
				1		4			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	47.0%	61.5%	0.76	59.9%	0.78	42.9%	1.10	45.9%	1.02
Obstetrics	12.1%	41.1%	0.29	39.5%	0.03	20.5%	0.59	10.7%	1.13
Pediatrics	0.0%	67.0%	N/A	66.9%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	38.3%	61.6%	0.62	61.8%	0.62	39.2%	0.98	37.3%	1.03
Average Census (Patients)									
Adult Medical-Surgical	12.2	24.9	0.49	26.8	0.46	9.2	1.32	11.9	1.02
Obstetrics	1.3	5.0	0.27	4.5	0.29	1.1	1.20	1.2	1.13
Pediatrics	0.0	1.7	N/A	2.8	N/A	0.0	N/A	0.0	N/A
Total Hospital	16.5	44.9	0.37	55.6	0.30	12.6	1.31	16.0	1.03
Average Length of Stay (Days)									
Adult Medical-Surgical	3.8	4.5	0.85	4.5	0.85	3.7	1.03	3.8	1.00
Obstetrics	2.1	2.4	0.88	2.6	0.83	2.0	1.05	2.1	1.02
Pediatrics	0.0	3.8	N/A	4.6	N/A	2.0	N/A	0.0	N/A
Total Hospital	3.7	4.9	0.76	5.1	0.73	3.8	0.98	3.8	0.97
Surgical Operations									
Inpatient	194	989	0.20	948	0.20	224	0.87	176	1.10
Outpatient	1,345	4,208	0.32	4,423	0.30	2,033	0.66	1,663	0.81
Inpatient as % of All Surgeries	12.6%	19.0%	0.66	17.6%	0.71	9.9%	1.27	9.6%	1.32
Outpatient Visits									
Non-Emergency Visits	81,834	131,799	0.62	185,542	0.44	77,115	1.06	84,186	0.97
Emergency Visits	21,076	16,822	1.25	18,373	1.15	11,550	1.82	20,302	1.04
Full-Time Equivalents (FTEs)									
Administrators	10.7	17.5	0.61	18.2	0.59	10.6	1.01	13.5	0.80
Nurses, Licensed	90.5	232.9	0.39	281.6	0.32	97.4	0.93	94.7	0.96
Ancillary Nursing Personnel	0.0	42.6	N/A	39.5	N/A	15.0	N/A	0.0	N/A
All Other Personnel	166.0	453.0	0.37	649.6	0.26	210.0	0.79	181.4	0.92
Total FTEs	267.2	746.0	0.36	989.0	0.27	333.0	0.80	289.5	0.92
FTEs per 100 Patient Census (Adjusted)									
Administrators	13.9	12.3	1.13	11.4	1.21	15.0	0.92	17.5	0.79
Nurses, Licensed	117.3	163.8	0.72	176.3	0.67	138.1	0.85	123.2	0.95
Ancillary Nursing Personnel	0.0	30.0	N/A	24.8	N/A	21.2	N/A	0.0	N/A
All Other Personnel	215.1	318.6	0.68	406.7	0.53	297.9	0.72	236.1	0.91
Total FTEs	346.2	524.6	0.66	619.1	0.56	472.2	0.73	376.8	0.92
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	Nurserv:	

rotai nospitai:	
Beds Set Up & Staffed	43
Discharges	1,627
Inpatient Days	6,011

Contract with: Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

Yes

Yes

**Medicare-certified Swing Beds:** Average Beds Used Discharges Inpatient Days

**Newborn Nursery:** 0 **Bassinets** 10 0 196 **Total Births** 0 Newborn Days 393

# 008 SSM Health St. Clare Hospital – Baraboo

Baraboo, WI 53913

Baraboo, WI 55915		Beds Set Up				Average	Average
Inpatient Service Area	Level of Service*	& Staffed 12/31/2023	Discharges & Transfers**	Patient Days of Care	Occupancy	Census (Patients)	Length of Stay (Days)
	Service	12/31/2023	Hansiers	oi Cale	Rate (%)	(Falletits)	(Days)
General Medical-Surgical		20	4 450	4.450	47.00/	40.0	2.2
Adult Medical-Surgical, Acute	1	26	1,159	4,456	47.0%	12.2	3.8
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	5	0	0	0	0.0%	0.0	0.0
Hospice	5	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	11	228	486	12.1%	1.3	2.1
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	1	6	251	1,069	48.8%	2.9	4.3
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care		0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	6	9	10.7	Surgical Personnel		3	3	5.0
Physicians & Dentists	2	3	3.1	Radiological Services Personnel		17	6	19.6
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		5	4	6.4
Dental Hygienists	0	0	0.0	Occupational Therapists		2	1	2.0
Registered Nurses	60	48	82.9	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		4	6	6.7
Licensed Practical Nurses	1	1	1.6	Physical Therapy Assistants/Aides		2	2	2.8
Ancillary Nursing Personnel	0	0	0.0	Recreational Therapists		0	0	0.0
Physician Assistants	1	0	1.0	Dietitians & Nutritionists		1	1	1.0
Nurse Practitioners	2	2	2.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	4	2	4.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		27	27	37.4
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		50	23	60.2
Pharmacy Personnel	5	2	5.5					
Clinical Laboratory Personnel	11	4	13.2		Total	204	147	267.2

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 008 SSM Health St. Clare Hospital - Baraboo

Baraboo, WI 53913			All GMS Ho	spitals	Analysis Are	ea	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	1 Value	Ratio	4 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$134,744,552	53.2%	48.2%	1.10	43.0%	1.24	47.9%	1.11	52.5%	1.01
Medical Assistance	\$36,607,604	14.5%	14.2%	1.02	12.2%	1.19	13.8%	1.04	15.0%	0.96
Commercial	\$70,258,977	27.7%	32.4%	0.86	35.7%	0.78	33.5%	0.83	28.0%	0.99
All Other	\$11,714,510	4.6%	5.2%	0.88	9.2%	0.50	4.8%	0.97	4.5%	1.02
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$108,236,462	42.7%	37.1%	1.15	33.3%	1.28	33.7%	1.27	41.6%	1.03
Medical Assistance	\$33,287,541	13.1%	11.2%	1.17	9.7%	1.35	10.5%	1.25	13.3%	0.98
Commercial	\$27,981,154	11.0%	14.9%	0.74	17.9%	0.62	14.1%	0.78	9.8%	1.13
Charity Care	\$2,784,202	1.1%	0.7%	1.51	0.6%	1.77	0.6%	1.80	0.3%	3.18
Bad Debt	-\$152,774	-0.1%	0.8%	N/A	0.9%	N/A	1.0%	N/A	1.9%	N/A
All Other	\$7,820,208	3.1%	3.1%	0.99	5.1%	0.61	2.9%	1.05	2.9%	1.05
Total Deductions	\$179,956,793	71.0%	67.9%	1.05	67.5%	1.05	62.8%	1.13	69.9%	1.02
Other Revenue & Net Gains of										
Other Revenue as % of Total		3.9%	6.4%	0.60	3.6%	1.07	6.2%	0.62	2.7%	1.40
Net Gains/Losses as % of N		28.3%	11.1%	2.56	53.3%	0.53	28.7%	0.99	37.8%	0.75
Expenses as % of Total Expenses										
Salary/Fringe Benefits	\$30,810,504	49.6%	41.6%	1.19	45.0%	1.10	47.2%	1.05	45.2%	1.10
Supplies & Services	\$27,310,812	44.0%	52.7%	0.83	48.7%	0.90	46.1%	0.95	48.1%	0.91
Capital Component	\$3,976,994	6.4%	5.7%	1.11	6.4%	1.00	6.7%	0.96	6.7%	0.95
Fiscal Statistics	φο,οτο,οσιτ	0.170			9. 1./0	!	9.1 ./9			
Operating Margin (%)		18.6%	6.4%	2.93	3.7%	4.99	6.7%	2.79	16.2%	1.15
Total Hospital Net Income (9	<b>%</b> )	24.2%	7.1%	3.41	7.7%	3.16	9.1%	2.66	23.6%	1.02
Return on Equity (%)	,,,,	39.3%	3.1%	12.84	3.8%	10.31	4.6%	8.53	9.0%	4.37
Current Ratio		2.6	2.9	0.90	3.0	0.85	14.3	0.33	26.4	0.10
Days in Net Patient Account	s Receivable	64.6	85.9	0.75	65.9	0.98	49.3	1.31	46.8	1.38
Average Payment Period	3 (CCCIVADIC	34.9	125.5	0.73	98.2	0.36	35.0	1.00	42.2	0.83
Equity Financing (%)		176.2%	57.8%	3.05	50.5%	3.49	57.4%	3.07	62.8%	2.81
Long-Term Debt to Equity R	atio	0.0	0.4	N/A	0.4	N/A	0.1	0.07 N/A	0.0	N/A
Times Interest Earned	allo	0.0	12.0	N/A	9.1	N/A	16.7	N/A N/A	0.0	N/A
Total Asset Turnover		1.5	0.4	3.54	0.5	3.17	0.5	3.07	0.0	4.36
		15.5	19.6	0.79	15.8	0.98	11.3	1.38	13.3	1.16
Average Age of Plant (Years										
Increase (Decrease) Total N		-2.5%	3.9%	N/A	7.9%	N/A	3.0%	N/A	6.3%	N/A
Outpatient Gross Revenue (	% of Total GPR)	78.7%	67.6%	1.16	64.7%	1.22	82.2%	0.96	79.1%	1.00
Net Revenue Statistics	Nia ala a mara	¢40.044	¢40,400	0.07	<b>#04.704</b>	0.00	#40 00C	4.00	Φ44 <del>7</del> C4	4 44
Inpatient Net Revenue per D	•	\$13,044	\$19,469	0.67	\$21,761	0.60	\$12,086	1.08	\$11,761	1.11
Inpatient Net Revenue per D		\$3,541	\$3,859	0.92	\$4,214	0.84	\$3,093	1.14	\$3,093	1.15
Outpatient Net Revenue per		\$505	\$875	0.58	\$819	0.62	\$740	0.68	\$593	0.85
Income Stat				ssets				ities & Fun	d Balances	
Gross Patient Revenue (GPR)	\$253,325,644		sh Equivalents		\$6,750		nt Liabilities		\$5	5,594,312
ess Deductions	\$179,956,793		t Receivables		\$12,988,263		Term Debt			\$0
Net Patient Revenue	\$73,368,851	Other Rece	eivables		\$43,469		Liabilities		-\$44	4,058,974
Plus Other Revenue	\$2,945,325					Sub	ototal		-\$38	3,464,662
Total Revenue	\$76,314,176		dings & Equipmer	nt (Net)	\$29,047,060	:				
										0.00 404
ess Expenses	\$62,098,310	Other Asse	ets		\$8,408,897		stricted Fund Ba			
Less Expenses Non-Operating Gains/Losses Net Income	\$62,098,310 \$5,620,930	Other Asset			\$8,408,897 \$50,494,439	Restr	stricted Fund Ba icted Fund Bala Liabilities & Fur	nce		3,959,101 \$347,289 0,494,439

## 009 Mayo Clinic Health System - Northland in Barron

1222 E Woodland Avenue

Barron, WI 54812 715-537-3186 Fiscal Year: 01/01 to 12/31

Type: GMS

Control:

Critical Access Hospital Other Not-For-Profit County: Barron

Analysis Area: West Central (5A)

Volume Group: 5

		All GMS Ho	ospitals	Analysis 5A	Area	Volume G 5	roup	FY 2023 vs.	. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	37.6%	61.5%	0.61	56.8%	0.66	54.8%	0.69	25.9%	1.46
Obstetrics	0.0%	41.1%	N/A	34.7%	N/A	34.5%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	37.6%	61.6%	0.61	54.3%	0.69	59.6%	0.63	28.9%	1.30
Average Census (Patients)									
Adult Medical-Surgical	5.6	24.9	0.23	12.6	0.45	15.8	0.36	5.4	1.04
Obstetrics	0.0	5.0	N/A	2.6	N/A	2.9	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	5.6	44.9	0.13	18.5	0.30	29.6	0.19	6.1	0.93
Average Length of Stay (Days)									
Adult Medical-Surgical	2.9	4.5	0.64	4.3	0.67	4.2	0.70	3.0	0.97
Obstetrics	0.0	2.4	N/A	2.3	N/A	2.3	N/A	2.1	0.00
Pediatrics	0.0	3.8	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	2.9	4.9	0.60	4.4	0.66	4.4	0.66	2.9	1.01
Surgical Operations									
Inpatient	22	989	0.02	358	0.06	409	0.05	56	0.39
Outpatient	758	4,208	0.18	2,715	0.28	2,735	0.28	597	1.27
Inpatient as % of All Surgeries	2.8%	19.0%	0.15	11.6%	0.24	13.0%	0.22	8.6%	0.33
Outpatient Visits									
Non-Emergency Visits	68,833	131,799	0.52	80,185	0.86	92,528	0.74	63,650	1.08
Emergency Visits	11,165	16,822	0.66	8,854	1.26	17,976	0.62	11,448	0.98
Full-Time Equivalents (FTEs)									
Administrators	1.0	17.5	0.06	10.4	0.10	12.7	0.08	1.0	1.00
Nurses, Licensed	83.7	232.9	0.36	132.4	0.63	137.2	0.61	100.9	0.83
Ancillary Nursing Personnel	10.9	42.6	0.25	20.9	0.52	29.9	0.36	11.6	0.94
All Other Personnel	182.8	453.0	0.40	273.9	0.67	239.1	0.76	121.7	1.50
Total FTEs	278.3	746.0	0.37	437.6	0.64	418.9	0.66	235.1	1.18
FTEs per 100 Patient Census (Adjusted)									
Administrators	1.6	12.3	0.13	13.2	0.12	10.9	0.15	1.9	0.83
Nurses, Licensed	134.0	163.8	0.82	167.9	0.80	117.7	1.14	194.9	0.69
Ancillary Nursing Personnel	17.4	30.0	0.58	26.5	0.65	25.6	0.68	22.4	0.78
All Other Personnel	292.8	318.6	0.92	347.5	0.84	205.0	1.43	235.2	1.25
Total FTEs	445.9	524.6	0.85	555.1	0.80	359.2	1.24	454.4	0.98
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	Nursery:	

Yes

Yes

Beds Set Up & Staffed 15
Discharges 713
Inpatient Days 2,060

ntract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

Average Beds Used
Discharges
Inpatient Days

Newborn N
5 Bassine
198 Total Bi
1,752 Newbo

wborn Nursery:
Bassinets 0
Total Births 0
Newborn Days 0

# **009 Mayo Clinic Health System - Northland in Barron** Barron, WI 54812

·		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	15	713	2,060	37.6%	5.6	2.9
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	3	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	2	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	1	0	1.0	Surgical Personnel	1	4	3.2
Physicians & Dentists	16	12	18.2	Radiological Services Personnel	15	8	17.8
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	4	8	7.1
Dental Hygienists	0	0	0.0	Occupational Therapists	1	3	3.5
Registered Nurses	18	75	67.7	Occupational Therapy Assistants/Aides	0	1	1.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists	5	5	8.2
Licensed Practical Nurses	0	10	5.5	Physical Therapy Assistants/Aides	3	3	4.3
Ancillary Nursing Personnel	2	16	10.9	Recreational Therapists	0	0	0.0
Physician Assistants	6	6	8.5	Dietitians & Nutritionists	0	1	0.5
Nurse Practitioners	4	9	8.0	Psychologists	0	0	0.0
Certified Registered Nurse Anesthetists	2	1	2.4	Social Workers	1	3	2.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals	22	11	26.8
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel	41	11	46.2
Pharmacy Personnel	4	15	8.9				
Clinical Laboratory Personnel	12	0	12.0		Total 165	214	278.3

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 009 Mayo Clinic Health System - Northland in Barron

Barron, WI 54812	- Northand in Barron		All GMS Ho	ospitals	Analysis A	rea	Volume G	Group	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	5A Value	Ratio	5 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$122,305,526	58.1%	48.2%	1.20	51.7%	1.12	51.3%	1.13	56.3%	1.03
Medical Assistance	\$23,961,094	11.4%	14.2%	0.80	12.2%	0.93	15.3%	0.74	13.0%	0.88
Commercial	\$54,622,292	25.9%	32.4%	0.80	31.5%	0.82	29.5%	0.88	26.6%	0.97
All Other	\$9,799,838	4.7%	5.2%	0.89	4.7%	1.00	3.8%	1.22	4.1%	1.14
Deductions as % of Total Gro										
Medicare	\$77,041,257	36.6%	37.1%	0.99	34.8%	1.05	39.7%	0.92	35.0%	1.05
Medical Assistance	\$16,738,572	7.9%	11.2%	0.71	8.8%	0.90	12.1%	0.66	9.1%	0.87
Commercial	\$14,084,138	6.7%	14.9%	0.45	10.5%	0.64	13.1%	0.51	6.5%	1.03
Charity Care	\$1,177,051	0.6%	0.7%	0.77	0.4%	1.48	0.8%	0.68	0.7%	0.75
Bad Debt	\$4,115,457	2.0%	0.8%	2.30	1.1%	1.71	1.2%	1.65	1.4%	1.37
All Other	\$5,007,413	2.4%	3.1%	0.76	3.0%	0.78	2.2%	1.06	2.1%	1.14
Total Deductions	\$118,163,888	56.1%	67.9%	0.83	58.7%	0.96	69.2%	0.81	54.8%	1.02
Other Revenue & Net Gains o		999. 1.79							9. 1.9.70	
Other Revenue as % of Total		2.5%	6.4%	0.39	4.2%	0.59	3.8%	0.65	1.7%	1.48
Net Gains/Losses as % of N		0.0%	11.1%	0.00	33.8%	0.00	15.2%	0.00	0.0%	2.43
Expenses as % of Total Expe							10.270			<del></del>
Salary/Fringe Benefits	\$34,593,041	45.1%	41.6%	1.08	48.8%	0.92	40.1%	1.12	46.5%	0.97
Supplies & Services	\$38,575,731;	50.2%	52.7%	0.95	46.5%	1.08	54.4%	0.92	48.2%	1.04
Capital Component	\$3,609,749	4.7%	5.7%	0.82	4.7%	1.00	5.5%	0.86	5.3%	0.88
Fiscal Statistics	Ψο,οοο,7 +ο.	7.1./9			<del> !</del> . /º	1.00	J			0.00
Operating Margin (%)		19.1%	6.4%	3.00	4.9%	3.91	5.0%	3.83	12.1%	1.58
Total Hospital Net Income (9	<b>%</b> )	19.1%	7.1%	2.69	7.2%	2.65	5.8%	3.28	12.1%	1.58
Return on Equity (%)	, o )	27.9%	3.1%	9.13	1.3%	21.40	2.3%	12.07	19.6%	1.42
Current Ratio		31.4	2.9	10.93	1.1	27.87	2.370	11.21	6.8	4.63
Days in Net Patient Account	s Peceivable	46.7	85.9	0.54	210.1	0.22	86.5	0.54	45.8	1.02
Average Payment Period	3 Necelvable	7.1	125.5	0.06	460.7	0.22	128.9	0.04	23.4	0.30
Equity Financing (%)		73.5%	57.8%	1.27	38.6%	1.90	62.5%	1.18	76.7%	0.96
Long-Term Debt to Equity R	atio	0.0	0.4	N/A	0.9	N/A	02.570	N/A	0.0	N/A
Times Interest Earned	allo	9,851.0	12.0	818.66	22.9	429.26	12.9	761.83	3,502.6	2.81
Total Asset Turnover		9,651.0	0.4	3.43	0.2	8.26	0.4	3.71	3,502.6 1.6	0.90
Average Age of Plant (Years		14.1	19.6	0.72	56.0	0.25	21.5	0.66	11.8	1.20
Increase (Decrease) Total N							0.2%			
		6.4%	3.9%	1.61	7.4% 76.6%	0.86		33.31	-3.6%	N/A
Outpatient Gross Revenue ( Net Revenue Statistics	% of Iolai GPR)	90.9%	67.6%	1.34	70.0%	1.19	74.2%	1.22	88.2%	1.03
	Nicoborgo	¢16 477	¢40.460	0.05	¢47.004	0.07	¢40 E04	1 22	¢46 625	0.00
Inpatient Net Revenue per D	•	\$16,477 \$3,839	\$19,469 \$3,859	0.85 0.99	\$17,024	0.97	\$12,524	1.32	\$16,635	0.99
Inpatient Net Revenue per D					\$3,633	1.06	\$2,770	1.39	\$3,413	1.12
Outpatient Net Revenue per		\$1,015	\$875	1.16	\$979	1.04	\$766	1.33	\$978	1.04
Income Stat				ssets				lities & Fun	d Balances	
Gross Patient Revenue (GPR)	\$210,688,750		sh Equivalents		\$70		nt Liabilities		\$^	1,447,962
Less Deductions	\$118,163,888		t Receivables		\$11,835,73	,	Term Debt			\$0
Net Patient Revenue	\$92,524,862	Other Rece	eivables		\$255,99		Liabilities			5,731,184
Plus Other Revenue	\$2,346,430						ototal		\$17	7,179,146
Total Revenue	\$94,871,292		dings & Equipme	nt (Net)	\$17,132,46					
Less Expenses	\$76,778,521	Other Asse	ets		\$35,563,82		stricted Fund B		\$47	7,609,578
Non-Operating Gains/Losses	\$1,760						icted Fund Bala			\$62,354
Net Income	\$18,094,531	Total Asset	s		\$64,788,72	4 Total	Liabilities & Fu	nd Balance	\$64	1,788,724

## 010 Marshfield Medical Center - Beaver Dam

707 South University Avenue Beaver Dam, WI 53916

920-887-7181

Fiscal Year: 01/01 to 12/31

Type: GMS

General Medical & Surgical

County: Analysis Area: Dodge Southern (1)

Volume Group: 5

Selected Utilization Statistics			All GMS Ho	ospitals	Analysis	Area	Volume G 5	roup	FY 2023 v	s. 2022
Occupancy Rate (%)         41.0%         61.5%         0.67         59.9%         0.68         54.8%         0.75         34.9%         1.17           Obstetrics         10.1%         41.1%         0.25         39.5%         0.03         34.5%         0.29         10.6%         0.96           Pediatrics         0.0%         67.0%         N/A         66.9%         N/A         0.0%         N/A         0.0%         N/A           Total Hospital         28.5%         61.6%         0.46         61.8%         0.46         59.6%         0.48         25.9%         1.10           Average Census (Patients)         10.2         24.9         0.41         26.8         0.38         15.8         0.65         8.7         1.17           Obstetrics         1.2         5.0         0.24         4.5         0.27         2.9         0.41         1.3         0.96           Pediatrics         1.2         5.0         0.24         4.5         0.27         2.9         0.41         1.3         0.96           Pediatrics         1.2         4.9         0.27         55.6         0.22         2.9         0.41         11.1         1.1         1.1         1.1         1.1		F1/ 0000	.,,	5 <i>''</i>	· '	5 "	_	5 "	E) / 0000	<b>5</b> .:
Adult Medical-Surgical         41.0%         61.5%         0.67         59.9%         0.68         54.8%         0.75         34.9%         1.17           Obstetrics         10.1%         41.1%         0.25         39.5%         0.03         34.5%         0.29         10.6%         0.96           Pediatrics         0.0%         67.0%         N/A         66.9%         N/A         0.0%         N/A         0.0%         0.96         0.96         0.96         N/A         0.0%         0.4         1.1         26.8         0.38         15.8         0.65         8.7         1.17         0.0%         0.27         2.9         0.41         1.13         0.96         0.96         0.96         0.96         0.96         0.96         0.96         0.97         2.9         0.41         1.11         1.1         1.1		FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Obstetrics										
Pediatrics										
Total Hospital   28.5%   61.6%   0.46   61.8%   0.46   59.6%   0.48   25.9%   1.10										
Average Census (Patients)         10.2         24.9         0.41         26.8         0.38         15.8         0.65         8.7         1.17           Obstetrics         1.2         5.0         0.24         4.5         0.27         2.9         0.41         1.3         0.96           Pediatrics         0.0         1.7         N/A         2.8         N/A         0.0         N/A         0.0         N/A           Total Hospital         12.2         44.9         0.27         55.6         0.22         29.6         0.41         11.1         1.10           Average Length of Stay (Days)         Adult Medical-Surgical         5.1         4.5         1.11         4.5         1.12         4.2         1.22         4.2         1.20           Obstetrics         2.9         2.4         1.21         2.6         1.14         2.3         1.26         2.9         0.99           Pediatrics         0.0         3.8         N/A         4.6         N/A         0.0         N/A           Total Hospital         4.7         4.9         0.97         5.1         0.93         4.4         1.08         5.8         0.82           Surgical Operations										
Adult Medical-Surgical         10.2         24.9         0.41         26.8         0.38         15.8         0.65         8.7         1.17           Obstetrics         1.2         5.0         0.24         4.5         0.27         2.9         0.41         1.3         0.96           Pediatrics         0.0         1.7         N/A         2.8         N/A         0.0         N/A         0.0         N/A           Total Hospital         12.2         44.9         0.27         55.6         0.22         29.6         0.41         11.1         1.10           Average Length of Stay (Days)           Adult Medical-Surgical         5.1         4.5         1.11         4.5         1.12         4.2         1.22         4.2         1.20           Obstetrics         2.9         2.4         1.21         2.6         1.14         2.3         1.26         2.9         0.99           Pediatrics         0.0         3.8         N/A         4.6         N/A         0.0         N/A         0.0         N/A           Total Hospital         4.7         4.9         0.97         5.1         0.93         4.4         1.08         5.8         0.82		28.5%	61.6%	0.46	61.8%	0.46	59.6%	0.48	25.9%	1.10
1.2   5.0   0.24   4.5   0.27   2.9   0.41   1.3   0.96     Pediatrics   0.0   1.7   N/A   2.8   N/A   0.0   N/A   0.0   N/A     Total Hospital   12.2   44.9   0.27   55.6   0.22   29.6   0.41   11.1   1.10     Average Length of Stay (Days)     Adult Medical-Surgical   5.1   4.5   1.11   4.5   1.12   4.2   1.22   4.2   1.20     Obstetrics   2.9   2.4   1.21   2.6   1.14   2.3   1.26   2.9   0.99     Pediatrics   0.0   3.8   N/A   4.6   N/A   0.0   N/A   0.0   N/A     Total Hospital   4.7   4.9   0.97   5.1   0.93   4.4   1.08   5.8   0.82     Surgical Operations		10.0	24.0	0.44	20.0	0.00	45.0	0.05	0.7	4 47
Pediatrics   1.2   1.7	<u> </u>									
Total Hospital   12.2   44.9   0.27   55.6   0.22   29.6   0.41   11.1   1.10										
Average Length of Stay (Days)           Adult Medical-Surgical         5.1         4.5         1.11         4.5         1.12         4.2         1.22         4.2         1.20           Obstetrics         2.9         2.4         1.21         2.6         1.14         2.3         1.26         2.9         0.99           Pediatrics         0.0         3.8         N/A         4.6         N/A         0.0         N/A         0.0         N/A           Total Hospital         4.7         4.9         0.97         5.1         0.93         4.4         1.08         5.8         0.82           Surgical Operations             Inpatient         156         989         0.16         948         0.16         409         0.38         204         0.76           Outpatient         3,095         4,208         0.74         4,423         0.70         2,735         1.13         1,755         1.76           Inpatient as % of All Surgeries         4.8%         19.0%         0.25         17.6%         0.27         13.0%         0.37         10.4%         0.46										
Adult Medical-Surgical         5.1         4.5         1.11         4.5         1.12         4.2         1.22         4.2         1.20           Obstetrics         2.9         2.4         1.21         2.6         1.14         2.3         1.26         2.9         0.99           Pediatrics         0.0         3.8         N/A         4.6         N/A         0.0         N/A         0.0         N/A           Total Hospital         4.7         4.9         0.97         5.1         0.93         4.4         1.08         5.8         0.82           Surgical Operations           Inpatient         156         989         0.16         948         0.16         409         0.38         204         0.76           Outpatient as % of All Surgeries         4.8%         19.0%         0.25         17.6%         0.27         13.0%         0.37         10.4%         0.46           Outpatient Visits         4.8%         19.0%         0.25         17.6%         0.27         13.0%         0.37         10.4%         0.46	Total Hospital	12.2	44.9	0.27	55.6	0.22	29.6	0.41	11.1	1.10
Obstetrics         2.9         2.4         1.21         2.6         1.14         2.3         1.26         2.9         0.99           Pediatrics         0.0         3.8         N/A         4.6         N/A         0.0         N/A         0.0         N/A           Total Hospital         4.7         4.9         0.97         5.1         0.93         4.4         1.08         5.8         0.82           Surgical Operations         Inpatient         989         0.16         948         0.16         409         0.38         204         0.76           Outpatient         3,095         4,208         0.74         4,423         0.70         2,735         1.13         1,755         1.76           Inpatient as % of All Surgeries         4.8%         19.0%         0.25         17.6%         0.27         13.0%         0.37         10.4%         0.46										
Pediatrics         0.0         3.8         N/A         4.6         N/A         0.0         N/A         0.0         N/A           Total Hospital         4.7         4.9         0.97         5.1         0.93         4.4         1.08         5.8         0.82           Surgical Operations           Inpatient         156         989         0.16         948         0.16         409         0.38         204         0.76           Outpatient as % of All Surgeries         4.8%         19.0%         0.25         17.6%         0.27         13.0%         0.37         10.4%         0.46           Outpatient Visits										
Total Hospital         4.7         4.9         0.97         5.1         0.93         4.4         1.08         5.8         0.82           Surgical Operations           Inpatient         156         989         0.16         948         0.16         409         0.38         204         0.76           Outpatient Inpatient as % of All Surgeries         4.8%         19.0%         0.25         17.6%         0.27         13.0%         0.37         10.4%         0.46           Outpatient Visits	Obstetrics									
Surgical Operations           Inpatient         156         989         0.16         948         0.16         409         0.38         204         0.76           Outpatient as % of All Surgeries         4.8%         19.0%         0.25         17.6%         0.27         13.0%         0.37         10.4%         0.46           Outpatient Visits	Pediatrics		3.8							N/A
Inpatient   156   989   0.16   948   0.16   409   0.38   204   0.76	Total Hospital	4.7	4.9	0.97	5.1	0.93	4.4	1.08	5.8	0.82
Outpatient     3,095     4,208     0.74     4,423     0.70     2,735     1.13     1,755     1.76       Inpatient as % of All Surgeries     4.8%     19.0%     0.25     17.6%     0.27     13.0%     0.37     10.4%     0.46       Outpatient Visits	Surgical Operations									
Inpatient as % of All Surgeries 4.8% 19.0% 0.25 17.6% 0.27 13.0% 0.37 10.4% 0.46  Outpatient Visits	Inpatient	156	989	0.16				0.38	204	0.76
Outpatient Visits	Outpatient	3,095	4,208	0.74				1.13	1,755	1.76
	Inpatient as % of All Surgeries	4.8%	19.0%	0.25	17.6%	0.27	13.0%	0.37	10.4%	0.46
	Outpatient Visits									
100,010	Non-Emergency Visits	103,875	131,799	0.79	185,542	0.56	92,528	1.12	73,295	1.42
Emergency Visits 11,939 16,822 0.71 18,373 0.65 17,976 0.66 11,988 1.00	Emergency Visits	11,939	16,822	0.71	18,373	0.65	17,976	0.66	11,988	1.00
Full-Time Equivalents (FTEs)	Full-Time Equivalents (FTEs)									
Administrators 3.0 17.5 0.17 18.2 0.16 12.7 0.24 5.0 0.60	Administrators	3.0	17.5	0.17				0.24	5.0	0.60
Nurses, Licensed 110.2 232.9 0.47 281.6 0.39 137.2 0.80 129.8 0.85	Nurses, Licensed	110.2	232.9	0.47	281.6			0.80	129.8	0.85
Ancillary Nursing Personnel 18.9 42.6 0.44 39.5 0.48 29.9 0.63 24.0 0.79	Ancillary Nursing Personnel	18.9	42.6	0.44				0.63	24.0	0.79
All Other Personnel 335.2 453.0 0.74 649.6 0.52 239.1 1.40 363.8 0.92	All Other Personnel	335.2	453.0	0.74				1.40	363.8	0.92
Total FTEs 467.3 746.0 0.63 989.0 0.47 418.9 1.12 522.6 0.89	Total FTEs	467.3	746.0	0.63	989.0	0.47	418.9	1.12	522.6	0.89
FTEs per 100 Patient Census (Adjusted)	FTEs per 100 Patient Census (Adjusted)									
Administrators 4.1 12.3 0.33 11.4 0.36 10.9 0.37 9.6 0.43	Administrators	4.1		0.33	11.4		10.9		9.6	
Nurses, Licensed 150.2 163.8 0.92 176.3 0.85 117.7 1.28 248.5 0.60	Nurses, Licensed		163.8	0.92	176.3			1.28	248.5	
Ancillary Nursing Personnel 25.8 30.0 0.86 24.8 1.04 25.6 1.01 45.9 0.56		25.8	30.0	0.86	24.8	1.04	25.6		45.9	0.56
All Other Personnel 456.7 318.6 1.43 406.7 1.12 205.0 2.23 696.9 0.66	All Other Personnel	456.7	318.6	1.43	406.7	1.12	205.0	2.23	696.9	0.66
Total FTEs 636.8 524.6 1.21 619.1 1.03 359.2 1.77 1,000.9 0.64	Total FTEs	636.8	524.6	1.21	619.1	1.03	359.2	1.77	1,000.9	0.64
Total Hospital: Contract with: Medicare-certified Swing Beds: Newborn Nursery:	Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	Nursery:	
Beds Set Up & Staffed 43 Health Maintenance Average Beds Used 0 Bassinets 12			e						-	12

Beds Set Up & Staffed 43
Discharges 946
Inpatient Days 4,471

ntract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

Yes Yes dicare-certified Swing Beds: Average Beds Used Discharges Inpatient Days Newborn Nursery:

0 Bassinets
0 Total Births
0 Newborn Days

12 156 328

# 010 Marshfield Medical Center - Beaver Dam

Beaver Dam, WI 53916

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	25	739	3,737	41.0%	10.2	5.1
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	12	152	444	10.1%	1.2	2.9
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0
Burn Care	3	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	6	56	290	13.2%	0.8	5.2
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	3	0	3.0	Surgical Personnel		7	3	7.8
Physicians & Dentists	20	7	21.6	Radiological Services Personnel		17	13	21.2
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		4	5	5.4
Dental Hygienists	0	0	0.0	Occupational Therapists		0	5	1.8
Registered Nurses	64	70	94.3	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	1	1	1.8	Physical Therapists		7	4	7.5
Licensed Practical Nurses	2	2	2.7	Physical Therapy Assistants/Aides		0	0	0.0
Ancillary Nursing Personnel	14	14	18.9	Recreational Therapists		0	0	0.0
Physician Assistants	4	3	4.9	Dietitians & Nutritionists		1	0	1.0
Nurse Practitioners	4	1	4.4	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	6	3	7.0	Social Workers		1	1	1.7
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		88	24	93.6
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		103	69	124.4
Pharmacy Personnel	14	2	14.5					
Clinical Laboratory Personnel	12	4	13.3		Total	387	236	467.3

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

## 010 Marshfield Medical Center - Beaver Dam

Beaver Dam, WI 53916	- Deaver Daili		All GMS Hospitals Analysis Area		ea	Volume G	FY 2023 vs. 2022				
			_	•	1		5	.			
Selected Financial Statistics		FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio	
Gross Revenue as % of Total											
Medicare	\$137,866,731	49.6%	48.2%	1.03	43.0%	1.15	51.3%	0.97	50.5%	0.98	
Medical Assistance	\$40,685,434	14.6%	14.2%	1.03	12.2%	1.20	15.3%	0.95	13.7%	1.06	
Commercial	\$90,319,131	32.5%	32.4%	1.00	35.7%	0.91	29.5%	1.10	31.8%	1.02	
All Other	\$9,360,090;	3.4%	5.2%	0.64	9.2%	0.37	3.8%	0.88	4.0%	0.85	
Deductions as % of Total Gro											
Medicare	\$111,442,848	40.1%	37.1%	1.08	33.3%	1.20	39.7%	1.01	37.8%	1.06	
Medical Assistance	\$32,522,200	11.7%	11.2%	1.05	9.7%	1.20	12.1%	0.97	10.5%	1.12	
Commercial	\$40,676,819	14.6%	14.9%	0.98	17.9%	0.82	13.1%	1.11	19.0%	0.77	
Charity Care	\$721,658	0.3%	0.7%	0.36	0.6%	0.42	0.8%	0.32	0.6%	0.47	
Bad Debt	\$10,548,520	3.8%	0.8%	4.47	0.9%	4.14	1.2%	3.20	1.1%	3.54	
All Other	\$5,605,294	2.0%	3.1%	0.64	5.1%	0.40	2.2%	0.90	2.4%	0.85	
Total Deductions	\$201,517,339;	72.4%	67.9%	1.07	67.5%	1.07	69.2%	1.05	71.3%	1.02	
Other Revenue & Net Gains o											
Other Revenue as % of Tota		3.7%	6.4%	0.57	3.6%	1.01	3.8%	0.96	5.0%	0.73	
Net Gains/Losses as % of N		N/A	11.1%	N/A	53.3%	N/A	15.2%	N/A	24.8%	N/A	
Expenses as % of Total Exper		44.50/	44.00/	4.00	45.00/	0.00	40.40/	4.00	40.00/	2.22	
Salary/Fringe Benefits	\$41,662,605	41.5%	41.6%	1.00	45.0%	0.92	40.1%	1.03	48.2%	0.86	
Supplies & Services	\$51,316,219	51.1%	52.7%	0.97	48.7%	1.05	54.4%	0.94	42.8%	1.19	
Capital Component	\$7,494,201:	7.5%	5.7%	1.30	6.4%	1.17	5.5%	1.36	9.0%	0.83	
Fiscal Statistics		00.00/	0.40/	<b>N1/A</b>	0.70/	N1/A	<b>5.00</b> /	N1/0	40.00/	0.00	
Operating Margin (%)	/ )	-26.2%	6.4%	N/A	3.7%	N/A	5.0%	N/A	-43.3%	0.60	
Total Hospital Net Income (9	<b>%</b> )	-16.4%	7.1%	N/A	7.7%	N/A	5.8%	N/A	-67.2%	0.24	
Return on Equity (%)		-0.5%	3.1%	N/A	3.8%	N/A	2.3%	N/A	-1.4%	0.35	
Current Ratio	B : 11	0.9	2.9	0.31	3.0	0.29	2.8	0.32	1.5	0.59	
Days in Net Patient Account	s Receivable	1,287.6	85.9	14.98	65.9	19.53	86.5	14.88	1,733.1	0.74	
Average Payment Period		2,629.5	125.5	20.95	98.2	26.79	128.9	20.40	1,506.5	1.75	
Equity Financing (%)		31.3%	57.8%	0.54	50.5%	0.62	62.5%	0.50	37.8%	0.83	
Long-Term Debt to Equity R	atio	1.3	0.4	3.31	0.4	3.09	0.3	4.24	1.2	1.09	
Times Interest Earned		-15.1	12.0	N/A	9.1	N/A	12.9	N/A	-45.5	0.33	
Total Asset Turnover		0.0	0.4	0.06	0.5	0.06	0.4	0.07	0.0	1.15	
Average Age of Plant (Years		149.4	19.6	7.64	15.8	9.43	21.5	6.96	124.0	1.20	
Increase (Decrease) Total N		7.1%	3.9%	1.79	7.9%	0.89	0.2%	36.94	-9.1%	N/A	
Outpatient Gross Revenue (	% of Total GPR)	89.1%	67.6%	1.32	64.7%	1.38	74.2%	1.20	85.5%	1.04	
Net Revenue Statistics	Nicobargo	¢44.040	¢40.460	0.61	¢04.764	0.55	¢40 E04	0.05	<b>ተ</b> ጋር 160	0.46	
Inpatient Net Revenue per D		\$11,912	\$19,469	0.61	\$21,761	0.55	\$12,524	0.95	\$26,162	0.46	
Inpatient Net Revenue per D	_	\$3,857	\$3,859	1.00	\$4,214	0.92	\$2,770	1.39	\$6,692	0.58	
Outpatient Net Revenue per		\$656	\$875	0.75	\$819	0.80	\$766	0.86	\$631	1.04	
Income Statement				sets	<b>*</b> 40.000.074			ities & Fun	d Balances		
Gross Patient Revenue (GPR)	\$278,231,387		sh Equivalents		-\$12,808,371		nt Liabilities			5,370,414	
Less Deductions	\$201,517,339		Receivables		\$270,627,028		Term Debt			2,290,701	
Net Patient Revenue	\$76,714,048	Other Receivables			\$219,577,908		Liabilities		\$131,289,257		
Plus Other Revenue	\$2,921,944		: 0 <b>-</b> :	4 /N1-4\	M4 440 004 000	Sub	total		\$1,979	,950,372	
Total Revenue	\$79,635,991		ings & Equipmen	ıt (Net)	\$1,113,004,988	i		.1	400	707 444	
Less Expenses	\$100,473,025	Other Asse	īS		\$1,293,275,930		stricted Fund Ba			3,727,111	
Non-Operating Gains/Losses	\$6,670,036	T-4-1 A	_		Φ0 000 077 400		icted Fund Bala			5,027,856	
Net Income	-\$14,166,998	Total Asset	S		\$2,883,677,483	iotal	Liabilities & Fur	ia Raiance	\$2,883	3,677,483	

## 011 Beloit Health System

1969 West Hart Road Beloit, WI 53511 608-324-5011

Fiscal Year: Type:

Control:

01/01 to 12/31

GMS

General Medical & Surgical Other Not-For-Profit

County: Analysis Area: Rock Southern (1)

/olume Group:	
---------------	--

	All GMS Hospitals		Analysis 1	Analysis Area 1		Volume Group 6		FY 2023 vs. 2022	
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	70.3%	61.5%	1.14	59.9%	1.17	62.5%	1.13	68.7%	1.02
Obstetrics	15.7%	41.1%	0.38	39.5%	0.06	35.5%	0.44	19.1%	0.83
Pediatrics	4.8%	67.0%	0.07	66.9%	0.07	90.3%	0.05	7.8%	0.61
Total Hospital	53.5%	61.6%	0.87	61.8%	0.87	61.3%	0.87	50.1%	1.07
Average Census (Patients)									
Adult Medical-Surgical	16.9	24.9	0.68	26.8	0.63	27.9	0.60	16.5	1.02
Obstetrics	2.4	5.0	0.47	4.5	0.52	4.2	0.56	2.9	0.83
Pediatrics	0.1	1.7	0.06	2.8	0.03	3.6	0.06	0.2	0.61
Total Hospital	51.9	44.9	1.16	55.6	0.93	54.3	0.96	48.6	1.07
Average Length of Stay (Days)									
Adult Medical-Surgical	4.8	4.5	1.06	4.5	1.06	4.4	1.09	4.5	1.06
Obstetrics	2.5	2.4	1.02	2.6	0.96	2.4	1.02	2.3	1.06
Pediatrics	1.6	3.8	0.42	4.6	0.34	3.4	0.46	1.8	0.87
Total Hospital	4.7	4.9	0.97	5.1	0.93	4.7	1.00	4.3	1.08
Surgical Operations									
Inpatient	953	989	0.96	948	1.01	1,120	0.85	847	1.13
Outpatient	4,064	4,208	0.97	4,423	0.92	5,321	0.76	3,789	1.07
Inpatient as % of All Surgeries	19.0%	19.0%	1.00	17.6%	1.08	17.4%	1.09	18.3%	1.04
Outpatient Visits									
Non-Emergency Visits	354,751	131,799	2.69	185,542	1.91	201,183	1.76	360,263	0.98
Emergency Visits	28,360	16,822	1.69	18,373	1.54	23,507	1.21	28,144	1.01
Full-Time Equivalents (FTEs)									
Administrators	6.0	17.5	0.34	18.2	0.33	18.1	0.33	7.0	0.86
Nurses, Licensed	277.8	232.9	1.19	281.6	0.99	312.2	0.89	324.3	0.86
Ancillary Nursing Personnel	30.1	42.6	0.71	39.5	0.76	44.9	0.67	31.3	0.96
All Other Personnel	803.2	453.0	1.77	649.6	1.24	592.5	1.36	790.9	1.02
Total FTEs	1,117.0	746.0	1.50	989.0	1.13	967.7	1.15	1,153.4	0.97
FTEs per 100 Patient Census (Adjusted)									
Administrators	2.6	12.3	0.21	11.4	0.23	9.7	0.27	3.2	0.80
Nurses, Licensed	119.8	163.8	0.73	176.3	0.68	167.7	0.71	149.4	0.80
Ancillary Nursing Personnel	13.0	30.0	0.43	24.8	0.52	24.1	0.54	14.4	0.90
All Other Personnel	346.3	318.6	1.09	406.7	0.85	318.3	1.09	364.3	0.95
Total FTEs	481.7	524.6	0.92	619.1	0.78	519.9	0.93	531.3	0.91
Total Hospital:	Contract with: Medicare-certified Swing Beds: Newborn Nui					Nursery:			

lotal Hospital:	
Beds Set Up & Staffed	97
Discharges	4,031
Inpatient Days	18,939

Contract with: Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

Yes Yes Medicare-certified Swing Beds: Average Beds Used 0 Discharges 0 Inpatient Days 0

**Newborn Nursery: Bassinets** 10 308 **Total Births** Newborn Days 624

# **011 Beloit Health System** Beloit, WI 53511

•		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	24	1,278	6,158	70.3%	16.9	4.8
Orthopedic	1	8	298	1,378	47.2%	3.8	4.6
Rehabilitation & Physical Medicine	5	0	0	0	0.0%	0.0	0.0
Hospice	3	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	1	7	493	2,204	0.0%	6.0	4.5
Pediatric, acute	2	2	22	35	4.8%	0.1	1.6
Obstetrics	1	15	350	862	15.7%	2.4	2.5
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	1	8	494	1,984	67.9%	5.4	4.0
Pediatric Intensive Care	4	0	0	0	0.0%	0.0	0.0
Burn Care	4	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	10	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	1	23	1,147	6,318	75.3%	17.3	5.5
Neonatal Intensive/Intermediate Care	4	0	0	0	0.0%	0.0	0.0
Other Intensive Care	4	0	0	0	0.0%	0.0	0.0
Subacute care	4	0	0	0	0.0%	0.0	0.0
Other inpatient	4	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	6	0	6.0	Surgical Personnel	7	5	8.3
Physicians & Dentists	63	5	63.5	Radiological Services Personnel	12	34	24.5
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	8	13	10.8
Dental Hygienists	0	0	0.0	Occupational Therapists	3	3	4.0
Registered Nurses	186	183	247.9	Occupational Therapy Assistants/Aides	1	1	1.5
Certified Nurse Midwives	0	0	0.0	Physical Therapists	10	6	12.3
Licensed Practical Nurses	8	4	11.2	Physical Therapy Assistants/Aides	10	4	11.8
Ancillary Nursing Personnel	11	38	30.1	Recreational Therapists	0	0	0.0
Physician Assistants	6	2	6.5	Dietitians & Nutritionists	3	3	3.7
Nurse Practitioners	18	1	18.8	Psychologists	2	0	2.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers	9	5	11.3
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals	109	93	133.0
Health Info Mgmt-Administrators/Technicians	15	3	16.8	All Other Personnel	308	204	385.1
Pharmacy Personnel	14	11	18.4				
Clinical Laboratory Personnel	17	19	27.6	1	Total 875	660	1,117.0

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

## 011 Beloit Health System

Beloit, WI 53511			All GMS Hos	spitals	Analysis Are	а	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	1 Value	Ratio	6 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$605,065,985	52.1%	48.2%	1.08	43.0%	1.21	44.9%	1.16	50.8%	1.03
Medical Assistance	\$192,684,575	16.6%	14.2%	1.17	12.2%	1.36	18.0%	0.92	18.7%	0.89
Commercial	\$347,766,359	29.9%	32.4%	0.92	35.7%	0.84	32.5%	0.92	29.2%	1.02
All Other	\$15,783,736	1.4%	5.2%	0.26	9.2%	0.15	4.6%	0.30	1.3%	1.05
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$506,108,839	43.6%	37.1%	1.18	33.3%	1.31	35.8%	1.22	42.2%	1.03
Medical Assistance	\$172,920,841	14.9%	11.2%	1.33	9.7%	1.53	14.0%	1.06	16.6%	0.90
Commercial	\$193,785,005	16.7%	14.9%	1.12	17.9%	0.93	13.9%	1.20	15.3%	1.09
Charity Care	\$399,928	0.0%	0.7%	0.05	0.6%	0.06	0.5%	0.06	0.2%	0.18
Bad Debt	\$12,081,390	1.0%	0.8%	1.23	0.9%	1.13	0.8%	1.25	1.6%	0.66
All Other	\$11,048,615	1.0%	3.1%	0.30	5.1%	0.19	2.9%	0.33	0.9%	1.05
Total Deductions	\$896,344,618	77.2%	67.9%	1.14	67.5%	1.14	67.9%	1.14	76.7%	1.01
Other Revenue & Net Gains of	or Losses									
Other Revenue as % of Tota	al Revenue	3.3%	6.4%	0.51	3.6%	0.91	6.1%	0.54	3.1%	1.05
Net Gains/Losses as % of N	let Income	103.7%	11.1%	9.37	53.3%	1.95	10.0%	10.38	105.4%	0.98
Expenses as % of Total Expe	nses .									
Salary/Fringe Benefits	\$147,255,818	53.9%	41.6%	1.30	45.0%	1.20	43.9%	1.23	54.7%	0.99
Supplies & Services	\$112,004,502	41.0%	52.7%	0.78	48.7%	0.84	49.1%	0.83	40.1%	1.02
Capital Component	\$13,894,899	5.1%	5.7%	0.89	6.4%	0.80	6.9%	0.73	5.2%	0.97
Fiscal Statistics	-									
Operating Margin (%)		0.3%	6.4%	0.05	3.7%	0.08	7.1%	0.04	0.3%	1.19
Total Hospital Net Income (	%)	-9.0%	7.1%	N/A	7.7%	N/A	7.8%	N/A	-5.0%	1.81
Return on Equity (%)		-8.1%	3.1%	N/A	3.8%	N/A	2.1%	N/A	-4.4%	1.84
Current Ratio		2.1	2.9	0.73	3.0	0.69	2.2	0.95	2.1	0.98
Days in Net Patient Account	ts Receivable	50.1	85.9	0.58	65.9	0.76	119.9	0.42	46.7	1.07
Average Payment Period		48.9	125.5	0.39	98.2	0.50	229.7	0.21	52.4	0.93
Equity Financing (%)		62.0%	57.8%	1.07	50.5%	1.23	53.3%	1.16	59.5%	1.04
Long-Term Debt to Equity R	atio	0.4	0.4	0.90	0.4	0.84	0.5	0.72	0.4	0.90
Times Interest Earned		-6.2	12.0	N/A	9.1	N/A	9.1	N/A	-2.9	2.11
Total Asset Turnover		1.0	0.4	2.29	0.5	2.05	0.3	3.68	0.9	1.06
Average Age of Plant (Years		19.0	19.6	0.97	15.8	1.20	25.3	0.75	19.2	0.99
Increase (Decrease) Total N		6.1%	3.9%	1.56	7.9%	0.77	4.1%	1.50	-0.5%	N/A
Outpatient Gross Revenue	(% of Total GPR)	77.6%	67.6%	1.15	64.7%	1.20	71.5%	1.09	77.6%	1.00
Net Revenue Statistics										
Inpatient Net Revenue per I		\$13,532	\$19,469	0.70	\$21,761	0.62	\$18,306	0.74	\$12,567	1.08
Inpatient Net Revenue per I		\$2,880	\$3,859	0.75	\$4,214	0.68	\$3,976	0.72	\$2,899	0.99
Outpatient Net Revenue per	r Visit	\$581	\$875	0.66	\$819	0.71	\$752	0.77	\$554	1.05
Income Statement				sets		1	Liabili	ities & Fun	d Balances	
Gross Patient Revenue (GPR)	\$1,161,300,655	Cash & Ca	sh Equivalents		\$23,029,233		nt Liabilities		\$35	5,410,000
Less Deductions	\$896,344,618		t Receivables		\$36,348,142	: Long-	Term Debt		\$61	1,419,429
Net Patient Revenue	\$264,956,037	Other Rece	eivables		\$5,577,710		Liabilities		\$9	9,353,272
Plus Other Revenue	\$9,027,565					Sub	ototal		\$106	5,182,701
Total Revenue	\$273,983,602		dings & Equipmen	nt (Net)	\$121,944,223					
Less Expenses	\$273,155,215	Other Asse	ets		\$92,724,900		stricted Fund Ba		\$173	3,441,507
Non-Operating Gains/Losses	-\$23,472,446	:					icted Fund Bala			\$0
Net Income	-\$22,644,059	Total Asset	S		\$279,624,208	Total	Liabilities & Fur	nd Balance	\$279	9,624,208

013 ThedaCare Medical Center - Berlin, Inc.

225 Memorial Drive Berlin, WI 54923 920-361-1313

Fiscal Year: 01/01 to 12/31

Type: GMS

Control:

Critical Access Hospital

Other Not-For-Profit

County: Analysis Area:

Green Lake Lake Winnebago (3)

Volume Group:

		All GMS Ho	spitals	Analysis 3	Area	Volume Group 3		FY 2023 vs.	. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	22.9%	61.5%	0.37	60.2%	0.38	32.8%	0.70	37.1%	0.62
Obstetrics	22.4%	41.1%	0.54	34.1%	0.02	18.9%	1.18	17.5%	1.28
Pediatrics	0.0%	67.0%	N/A	39.5%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	31.4%	61.6%	0.51	57.4%	0.55	35.7%	0.88	43.4%	0.72
Average Census (Patients)							9,99		
Adult Medical-Surgical	3.9	24.9	0.16	23.5	0.17	5.6	0.69	6.3	0.62
Obstetrics	0.7	5.0	0.13	4.7	0.14	0.8	0.82	0.5	1.28
Pediatrics	0.0	1.7	N/A	0.5	N/A	0.0	N/A	0.0	N/A
Total Hospital	7.9	44.9	0.17	34.4	0.23	8.1	0.98	10.8	0.72
Average Length of Stay (Days)									
Adult Medical-Surgical	3.5	4.5	0.76	4.0	0.86	3.8	0.91	4.4	0.79
Obstetrics	2.1	2.4	0.88	2.4	0.90	2.1	1.02	2.0	1.04
Pediatrics	0.0	3.8	N/A	3.3	N/A	0.0	N/A	0.0	N/A
Total Hospital	3.3	4.9	0.69	4.2	0.80	3.8	0.88	4.1	0.81
Surgical Operations									
Inpatient	150	989	0.15	966	0.16	135	1.11	329	0.46
Outpatient	2,923	4,208	0.69	5,983	0.49	1,616	1.81	3,147	0.93
Inpatient as % of All Surgeries	4.9%	19.0%	0.26	13.9%	0.35	7.7%	0.63	9.5%	0.52
Outpatient Visits									
Non-Emergency Visits	42,828	131,799	0.32	87,094	0.49	55,406	0.77	42,780	1.00
Emergency Visits	7,965	16,822	0.47	15,140	0.53	8,784	0.91	8,183	0.97
Full-Time Equivalents (FTEs)									
Administrators	9.0	17.5	0.51	11.2	0.80	10.8	0.83	8.0	1.13
Nurses, Licensed	52.4	232.9	0.22	165.8	0.32	65.3	0.80	56.4	0.93
Ancillary Nursing Personnel	1.7	42.6	0.04	14.8	0.12	8.4	0.20	3.4	0.50
All Other Personnel	116.9	453.0	0.26	252.7	0.46	151.7	0.77	127.0	0.92
Total FTEs	180.0	746.0	0.24	444.5	0.40	236.3	0.76	194.8	0.92
FTEs per 100 Patient Census (Adjusted)									
Administrators	21.5	12.3	1.75	9.5	2.27	21.5	1.00	14.2	1.51
Nurses, Licensed	124.9	163.8	0.76	140.0	0.89	129.7	0.96	100.0	1.25
Ancillary Nursing Personnel	4.1	30.0	0.14	12.5	0.33	16.8	0.24	6.0	0.67
All Other Personnel	278.9	318.6	0.88	213.4	1.31	301.4	0.93	225.1	1.24
Total FTEs	429.4	524.6	0.82	375.4	1.14	469.3	0.91	345.3	1.24
Total Hospital:	ontract with:		Medi	care-certified S	wing Beds:		Newborn	Nurserv:	

Total Hospital: Beds Set Up & Staffed 25 Discharges 859 Inpatient Days 2,868 Contract with: Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

Yes

Yes

**Medicare-certified Swing Beds:** Average Beds Used Discharges Inpatient Days

**Newborn Nursery:** 0 **Bassinets** 0 108 **Total Births** 0 Newborn Days 191

6

### 013 ThedaCare Medical Center - Berlin, Inc.

Berlin, WI 54923

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	17	409	1,418	22.9%	3.9	3.5
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	3	0	22	73	0.0%	0.2	3.3
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	3	115	245	22.4%	0.7	2.1
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	2	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	5	311	1,132	62.0%	3.1	3.6
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	9	0	9.0	Surgical Personnel		4	3	4.7
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		11	3	12.6
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		2	3	2.8
Dental Hygienists	0	0	0.0	Occupational Therapists		2	0	2.0
Registered Nurses	40	32	52.4	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		4	2	4.5
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		5	0	5.0
Ancillary Nursing Personnel	1	2	1.7	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		26	5	28.4
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		41	12	45.6
Pharmacy Personnel	4	1	4.5					
Clinical Laboratory Personnel	5	2	5.8		Total	155	65	180.0

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

### 013 ThedaCare Medical Center - Berlin, Inc.

013 ThedaCare Medical Center Berlin, WI 54923	Bornii, mo.		All GMS Hos	spitals	Analysis Are	ea	Volume Gr	oup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	3 Value	Ratio	3 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$82,156,583	53.3%	48.2%	1.11	49.9%	1.07	50.4%	1.06	53.9%	0.99
Medical Assistance	\$16,454,488	10.7%	14.2%	0.75	11.2%	0.95	11.9%	0.89	11.5%	0.93
Commercial	\$53,721,454	34.8%	32.4%	1.08	35.7%	0.97	34.9%	1.00	33.1%	1.05
All Other	\$1,938,228	1.3%	5.2%	0.24	3.1%	0.40	2.7%	0.46	1.6%	0.80
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$59,022,565	38.3%	37.1%	1.03	36.8%	1.04	34.8%	1.10	37.8%	1.01
Medical Assistance	\$12,875,959	8.3%	11.2%	0.75	8.8%	0.95	8.4%	0.99	8.8%	0.95
Commercial	\$21,887,156	14.2%	14.9%	0.95	16.3%	0.87	13.4%	1.06	14.1%	1.01
Charity Care	\$1,147,875	0.7%	0.7%	1.02	0.8%	0.96	0.7%	1.08	0.8%	0.99
Bad Debt	\$2,778,203	1.8%	0.8%	2.12	0.7%	2.43	1.0%	1.88	1.5%	1.19
All Other	\$789,672	0.5%	3.1%	0.16	1.8%	0.29	1.9%	0.28	0.7%	0.76
Total Deductions	\$98,501,430	63.8%	67.9%	0.94	65.2%	0.98	60.1%	1.06	63.6%	1.00
Other Revenue & Net Gains of										
Other Revenue as % of Tota		0.6%	6.4%	0.10	2.4%	0.26	3.7%	0.17	4.2%	0.15
Net Gains/Losses as % of N		0.3%	11.1%	0.03	16.2%	0.02	21.8%	0.02	N/A	N/A
Expenses as % of Total Expe							<del>-</del>			
Salary/Fringe Benefits	\$25,656,663	43.9%	41.6%	1.06	38.2%	1.15	46.1%	0.95	45.0%	0.98
Supplies & Services	\$27,651,514;	47.3%	52.7%	0.90	56.2%	0.84	46.6%	1.02	46.6%	1.02
Capital Component	\$5,095,609	8.7%	5.7%	1.52	5.6%	1.54	7.3%	1.20	8.4%	1.04
Fiscal Statistics	φο,σοσ,σοσί					! ! !		:::		
Operating Margin (%)		-4.1%	6.4%	N/A	11.1%	N/A	8.5%	N/A	15.7%	N/A
Total Hospital Net Income (9	%)	-4.1%	7.1%	N/A	13.0%	N/A	10.7%	N/A	15.7%	N/A
Return on Equity (%)	,,,,	-3.0%	3.1%	N/A	9.2%	N/A	2.9%	N/A	13.9%	N/A
Current Ratio		-4,577.8	2.9	N/A	27.3	N/A	1.7	N/A	7.6	N/A
Days in Net Patient Account	s Receivable	38.6	85.9	0.45	50.2	0.77	136.5	0.28	54.1	0.71
Average Payment Period	S 1 (SSS) VABIO	0.0	125.5	N/A	13.9	N/A	286.0	N/A	24.6	N/A
Equity Financing (%)		98.7%	57.8%	1.71	94.3%	1.05	49.5%	1.99	95.4%	1.03
Long-Term Debt to Equity R	atio	0.0	0.4	0.03	0.0	61.77	0.6	0.02	0.0	N/A
Times Interest Earned	allo	0.0	12.0	N/A	761.1	N/A	15.7	N/A	0.0	N/A
Total Asset Turnover		0.7	0.4	1.69	0.7	1.04	0.3	2.75	0.9	0.82
Average Age of Plant (Years	•1	4.9	19.6	0.25	8.8	0.55	26.1	0.19	8.5	0.57
Increase (Decrease) Total N		-2.2%	3.9%	N/A	5.6%	N/A	9.7%	0.13 N/A	3.2%	N/A
Outpatient Gross Revenue (		81.5%	67.6%	1.21	71.7%	1.14	84.3%	0.97	80.9%	1.01
Net Revenue Statistics	70 OF IOLAI GFIX)	01.379	07.0%			!:!#	04.570	0.97	00.970	1.01
Inpatient Net Revenue per [	Discharge	\$12,525	\$19,469	0.64	\$13,116	0.95	\$14,823	0.84	\$10,957	1.14
Inpatient Net Revenue per I		\$3,804	\$3,859	0.04	\$3,156	1.21	\$3,524	1.08	\$2,674	1.14
Outpatient Net Revenue per		\$3,00 <del>4</del> \$941	\$875		\$911	1.03	\$832	1.13		0.98
		ψ9 <del>4</del> I		1.08	фэп	1.03			\$960	0.90
Income Stat			_	sets	<b>#</b> 40.040.070			ties & Fun	d Balances	<b>04.070</b>
Gross Patient Revenue (GPR)	\$154,270,754		sh Equivalents		\$12,813,670		nt Liabilities		•	-\$4,670
_ess Deductions	\$98,501,430		Receivables		\$5,898,537	, 0	Term Debt		\$1	,009,782
Net Patient Revenue	\$55,769,324	Other Rece	eivables		\$0		Liabilities			\$0
Plus Other Revenue	\$354,531			( /N	<b>AFO</b> 151 700	Sub	total		\$1	1,005,112
Total Revenue	\$56,123,857		lings & Equipmen	it (Net)	\$56,151,789		<del></del>		<b>4</b>	. =0.4.0.10
Less Expenses	\$58,403,786	Other Asse	ets		\$2,666,057		stricted Fund Ba		\$76	5,524,943
Non-Operating Gains/Losses	-\$7,790				<b>4</b>		icted Fund Balaı		_	\$0
Net Income	-\$2,287,719	Total Asset	S		\$77,530,053	Total	Liabilities & Fun	d Balance	\$77	,530,055

### 014 Black River Memorial Hospital

711 West Adams Street Black River Falls, WI 54615 715-284-5361

Fiscal Year: 01/01 to 12/31

Type: GMS

Control:

Critical Access Hospital Other Not-For-Profit

County: Jackson Analysis Area:

Southwestern (5B)

Volume Group:

		All GMS Ho	spitals	Analysis 5B	Area	Volume Group 3		FY 2023 vs.	. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	49.0%	61.5%	0.80	47.2%	1.04	32.8%	1.50	30.4%	1.61
Obstetrics	10.3%	41.1%	0.25	53.6%	0.01	18.9%	0.54	13.3%	0.77
Pediatrics	0.0%	67.0%	N/A	32.3%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	37.5%	61.6%	0.61	51.9%	0.72	35.7%	1.05	24.9%	1.51
Average Census (Patients)								<del></del>	
Adult Medical-Surgical	8.8	24.9	0.35	17.2	0.51	5.6	1.58	5.5	1.61
Obstetrics	0.5	5.0	0.10	4.4	0.12	0.8	0.63	0.7	0.77
Pediatrics	0.0	1.7	N/A	0.6	N/A	0.0	N/A	0.0	N/A
Total Hospital	9.4	44.9	0.21	28.6	0.33	8.1	1.17	6.2	1.51
Average Length of Stay (Days)									
Adult Medical-Surgical	7.2	4.5	1.58	3.7	1.96	3.8	1.89	4.4	1.63
Obstetrics	1.8	2.4	0.75	2.0	0.90	2.1	0.86	2.4	0.77
Pediatrics	0.0	3.8	N/A	2.4	N/A	0.0	N/A	0.0	N/A
Total Hospital	6.8	4.9	1.40	4.2	1.61	3.8	1.79	3.0	2.28
Surgical Operations									
Inpatient	87	989	0.09	840	0.10	135	0.65	122	0.71
Outpatient	2,155	4,208	0.51	3,492	0.62	1,616	1.33	1,678	1.28
Inpatient as % of All Surgeries	3.9%	19.0%	0.20	19.4%	0.20	7.7%	0.50	6.8%	0.57
Outpatient Visits									
Non-Emergency Visits	10,310	131,799	0.08	137,645	0.07	55,406	0.19	9,375	1.10
Emergency Visits	10,254	16,822	0.61	15,585	0.66	8,784	1.17	7,817	1.31
Full-Time Equivalents (FTEs)									
Administrators	20.0	17.5	1.14	13.0	1.54	10.8	1.85	24.0	0.83
Nurses, Licensed	60.2	232.9	0.26	152.9	0.39	65.3	0.92	75.0	0.80
Ancillary Nursing Personnel	19.3	42.6	0.45	23.1	0.83	8.4	2.28	16.7	1.16
All Other Personnel	167.8	453.0	0.37	424.9	0.39	151.7	1.11	171.4	0.98
Total FTEs	267.3	746.0	0.36	613.9	0.44	236.3	1.13	287.1	0.93
FTEs per 100 Patient Census (Adjusted)									
Administrators	37.3	12.3	3.03	7.6	4.92	21.5	1.73	58.2	0.64
Nurses, Licensed	112.3	163.8	0.69	89.3	1.26	129.7	0.87	181.7	0.62
Ancillary Nursing Personnel	35.9	30.0	1.20	13.5	2.66	16.8	2.14	40.4	0.89
All Other Personnel	312.8	318.6	0.98	248.3	1.26	301.4	1.04	415.3	0.75
Total FTEs	498.2	524.6	0.95	358.8	1.39	469.3	1.06	695.6	0.72
Total Hospital: 0	Contract with:		Medi	care-certified S	vina Beds:		Newborn	Nurserv:	

Total Hospital: Beds Set Up & Staffed 25 Discharges 503 Inpatient Days 3,425 Contract with: Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

**Medicare-certified Swing Beds:** Average Beds Used Discharges Inpatient Days

Yes

Yes

**Newborn Nursery:** 0 **Bassinets** 58 **Total Births** 1,165

0 104 166 Newborn Days

# **014 Black River Memorial Hospital** Black River Falls, WI 54615

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	18	449	3,222	49.0%	8.8	7.2
Orthopedic	5	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	5	0	0	0	0.0%	0.0	0.0
Hospice	2	1	6	15	4.1%	0.0	2.5
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	5	1	0	0	0.0%	0.0	0.0
Obstetrics	1	5	104	188	10.3%	0.5	1.8
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	5	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	20	0	20.0	Surgical Personnel		4	0	4.0
Physicians & Dentists	1	13	4.9	Radiological Services Personnel		8	4	10.6
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		7	2	7.0
Dental Hygienists	0	0	0.0	Occupational Therapists		1	1	1.6
Registered Nurses	41	19	52.1	Occupational Therapy Assistants/Aides		0	1	0.1
Certified Nurse Midwives	0	0	0.0	Physical Therapists		2	3	3.4
Licensed Practical Nurses	0	1	0.7	Physical Therapy Assistants/Aides		2	0	2.0
Ancillary Nursing Personnel	16	4	19.3	Recreational Therapists		0	0	0.0
Physician Assistants	3	5	3.8	Dietitians & Nutritionists		0	1	0.7
Nurse Practitioners	5	2	5.7	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	4	1.8	Social Workers		1	1	1.7
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		20	3	21.0
Health Info Mgmt-Administrators/Technicians	2	0	2.0	All Other Personnel		76	12	85.1
Pharmacy Personnel	4	1	4.0					
Clinical Laboratory Personnel	8	1	8.9		Total	228	78	267.3

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

# 014 Black River Memorial Hospital

Black River Falls, WI 54615	, ital		All GMS Hos	spitals	Analysis Are	ea	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	5B Value	Ratio	3 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$45,632,727	47.7%	48.2%	0.99	47.0%	1.02	50.4%	0.95	46.0%	1.04
Medical Assistance	\$16,540,647	17.3%	14.2%	1.22	10.2%	1.70	11.9%	1.45	18.9%	0.91
Commercial	\$32,280,443	33.7%	32.4%	1.04	34.4%	0.98	34.9%	0.97	33.7%	1.00
All Other	\$1,221,860	1.3%	5.2%	0.24	8.4%	0.15	2.7%	0.47	1.4%	0.91
Deductions as % of Total Gro	oss Patient Revenue									
Medicare	\$14,181,162	14.8%	37.1%	0.40	34.0%	0.44	34.8%	0.43	15.6%	0.95
Medical Assistance	\$8,748,753	9.1%	11.2%	0.82	8.1%	1.12	8.4%	1.09	12.4%	0.74
Commercial	\$8,004,906	8.4%	14.9%	0.56	15.7%	0.53	13.4%	0.63	7.7%	1.09
Charity Care	\$437,849	0.5%	0.7%	0.63	1.1%	0.42	0.7%	0.66	1.1%	0.43
Bad Debt	\$2,918,835	3.1%	0.8%	3.60	0.9%	3.38	1.0%	3.18	2.2%	1.37
All Other	\$30	0.0%	3.1%	0.00	6.3%	0.00	1.9%	0.00	0.4%	0.00
Total Deductions	\$34,291,535	35.8%	67.9%	0.53	66.1%	0.54	60.1%	0.60	39.3%	0.91
Other Revenue & Net Gains of										
Other Revenue as % of Total		1.7%	6.4%	0.27	22.5%	0.08	3.7%	0.47	3.2%	0.53
Net Gains/Losses as % of N	Net Income	90.4%	11.1%	8.17	110.0%	0.82	21.8%	4.16	68.8%	1.31
Expenses as % of Total Expe										
Salary/Fringe Benefits	\$34,686,207	56.6%	41.6%	1.36	54.1%	1.05	46.1%	1.23	55.3%	1.02
Supplies & Services	\$22,359,866	36.5%	52.7%	0.69	41.9%	0.87	46.6%	0.78	37.0%	0.98
Capital Component	\$4,263,559	7.0%	5.7%	1.21	4.0%	1.74	7.3%	0.96	7.7%	0.90
Fiscal Statistics										
Operating Margin (%)		1.8%	6.4%	0.29	-0.2%	N/A	8.5%	0.21	-2.5%	N/A
Total Hospital Net Income (	%)	16.3%	7.1%	2.30	2.0%	8.15	10.7%	1.53	-8.5%	N/A
Return on Equity (%)	,	11.9%	3.1%	3.90	1.6%	7.38	2.9%	4.14	-5.3%	N/A
Current Ratio		9.3	2.9	3.25	31.1	0.30	1.7	5.43	3.5	2.64
Days in Net Patient Accoun	ts Receivable	60.4	85.9	0.70	60.3	1.00	136.5	0.44	60.5	1.00
Average Payment Period		37.6	125.5	0.30	10.3	3.66	286.0	0.13	58.5	0.64
Equity Financing (%)		71.9%	57.8%	1.24	87.7%	0.82	49.5%	1.45	67.5%	1.06
Long-Term Debt to Equity F	Ratio	0.0	0.4	0.04	0.1	0.25	0.6	0.02	0.3	0.04
Times Interest Earned		18.4	12.0	1.53	12.7	1.45	15.7	1.18	-5.6	N/A
Total Asset Turnover		0.6	0.4	1.46	0.8	0.79	0.3	2.37	0.7	0.95
Average Age of Plant (Year	s)	14.3	19.6	0.73	10.0	1.43	26.1	0.55	12.3	1.16
Increase (Decrease) Total N		9.6%	3.9%	2.43	-2.2%	N/A	9.7%	0.99	1.9%	4.95
Outpatient Gross Revenue		88.5%	67.6%	1.31	82.8%	1.07	84.3%	1.05	84.1%	1.05
Net Revenue Statistics										
Inpatient Net Revenue per I	Discharge	\$17,747	\$19,469	0.91	\$19,060	0.93	\$14,823	1.20	\$18,414	0.96
Inpatient Net Revenue per I		\$2,588	\$3,859	0.67	\$4,078	0.63	\$3,524	0.73	\$4,268	0.61
Outpatient Net Revenue pe	-	\$2,597	\$875	2.97	\$880	2.95	\$832	3.12	\$2,461	1.06
Income State			•	sets		:	•	-	d Balances	
Gross Patient Revenue (GPR)	\$95,675,677	Cash & Ca	sh Equivalents		\$10,497,549	Curre	ent Liabilities			5,989,185
Less Deductions	\$34,291,535		Receivables		\$10,159,997		-Term Debt			,006,317
Net Patient Revenue	\$61,384,142	Other Rece			\$477,370		Liabilities			,166,897
Plus Other Revenue	\$1,071,720				,, <b></b>		ototal			3,162,399
Total Revenue	\$62,455,862	Land. Build	lings & Equipmer	nt (Net)	\$26,335,723				7=0	, - ,
Less Expenses	\$61,309,632	Other Asse		` -7	\$52,629,856	Unres	stricted Fund Ba	lance	\$71	,938,096
Non-Operating Gains/Losses	\$10,802,619				, - , , 0		icted Fund Bala		<b>4.</b> .	\$0
Net Income	\$11,948,849	Total Asset	S		\$100,100,495		Liabilities & Fun		\$100	,100,495
	ψ11,010,040	10.017.0000	-		Ψ100,100,100	· · · · · ·	asimaso	Dalarioo	Ψ100	, , , , , , , , , , , , , , , , , , , ,

# 015 Mayo Clinic Health System - Chippewa Valley in Bloomer

1501 Thompson Street Bloomer, WI 54724

715-568-2000

Fiscal Year: Type:

Control:

01/01 to 12/31 GMS

Critical Access Hospital

Other Not-For-Profit

County: Analysis Area: Chippewa West Central (5A)

Volume Group:

713-308-2000	Control. Other Not-Front								
		All GMS Ho	spitals	Analysis <i>i</i>	Area	Volume G	roup	FY 2023 vs	s. 2022
				5A		2			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	12.4%	61.5%	0.20	56.8%	0.22	19.5%	0.64	17.6%	0.71
Obstetrics	0.0%	41.1%	N/A	34.7%	N/A	12.6%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	12.4%	61.6%	0.20	54.3%	0.23	19.6%	0.63	17.6%	0.71
Average Census (Patients)									
Adult Medical-Surgical	2.7	24.9	0.11	12.6	0.22	2.6	1.06	1.4	1.95
Obstetrics	0.0	5.0	N/A	2.6	N/A	0.5	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	2.7	44.9	0.06	18.5	0.15	2.9	0.95	1.4	1.95
Average Length of Stay (Days)									
Adult Medical-Surgical	3.5	4.5	0.77	4.3	0.81	3.6	0.96	3.1	1.13
Obstetrics	0.0	2.4	N/A	2.3	N/A	1.8	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	3.5	4.9	0.72	4.4	0.79	3.2	1.08	3.1	1.13
Surgical Operations									
Inpatient	0	989	N/A	358	N/A	169	N/A	0	N/A
Outpatient	0	4,208	N/A	2,715	N/A	1,744	N/A	0	N/A
Inpatient as % of All Surgeries	0.0%	19.0%	N/A	11.6%	N/A	8.9%	N/A	0.0%	N/A
Outpatient Visits									
Non-Emergency Visits	50,011	131,799	0.38	80,185	0.62	28,500	1.75	46,793	1.07
Emergency Visits	3,781	16,822	0.22	8,854	0.43	5,439	0.70	3,680	1.03
Full-Time Equivalents (FTEs)									
Administrators	0.0	17.5	N/A	10.4	N/A	5.9	N/A	0.0	N/A
Nurses, Licensed	57.1	232.9	0.24	132.4	0.43	39.4	1.45	51.4	1.11
Ancillary Nursing Personnel	7.1	42.6	0.17	20.9	0.34	6.0	1.18	10.6	0.67
All Other Personnel	113.1	453.0	0.25	273.9	0.41	78.1	1.45	88.8	1.27
Total FTEs	177.2	746.0	0.24	437.6	0.40	129.4	1.37	150.8	1.18
FTEs per 100 Patient Census (Adjusted)									
Administrators	0.0	12.3	N/A	13.2	N/A	29.9	N/A	0.0	N/A
Nurses, Licensed	334.1	163.8	2.04	167.9	1.99	199.9	1.67	539.2	0.62
Ancillary Nursing Personnel	41.4	30.0	1.38	26.5	1.56	30.4	1.36	111.5	0.37
All Other Personnel	662.4	318.6	2.08	347.5	1.91	396.6	1.67	932.1	0.71
Total FTEs	1,037.9	524.6	1.98	555.1	1.87	656.8	1.58	1,582.8	0.66
Total Hospital:	Contract with:		Medic	are-certified Sv	wing Beds:		Newborn	Nursery:	
Beds Set Up & Staffed 22	Health Maintenance			erage Beds Use		8	Bassi	nets	0

Beds Set Up & Staffed Discharges 285 Inpatient Days 998

Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

Yes

Yes

Average Beds Used Discharges Inpatient Days

179 3,079

Bassinets **Total Births** Newborn Days

0

0

# **015 Mayo Clinic Health System - Chippewa Valley in Bloomer** Bloomer, WI 54724

·		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care ´	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	22	285	998	12.4%	2.7	3.5
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	3	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	2	0	0	0	0.0%	0.0	0.0
Other inpatient	3_	0	0_	0_	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	I	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	0	0	0.0	Surgical Personnel		0	0	0.0
Physicians & Dentists	10	3	11.7	Radiological Services Personnel		0	9	7.4
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		2	10	5.3
Dental Hygienists	0	0	0.0	Occupational Therapists		2	1	2.6
Registered Nurses	10	62	47.2	Occupational Therapy Assistants/Aides		0	1	0.8
Certified Nurse Midwives	0	0	0.0	Physical Therapists		3	5	6.0
Licensed Practical Nurses	5	6	8.0	Physical Therapy Assistants/Aides		2	5	4.9
Ancillary Nursing Personnel	0	11	7.1	Recreational Therapists		0	0	0.0
Physician Assistants	3	5	6.0	Dietitians & Nutritionists		0	2	8.0
Nurse Practitioners	1	2	1.9	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		1	2	1.3
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		15	6	18.5
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		19	12	27.3
Pharmacy Personnel	0	12	2.4					
Clinical Laboratory Personnel	8	4	10.7		Total	87	161	177.2

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

015 Mayo Clinic Health System - Chippewa Valley in Bloomer

Bloomer, WI 54724	•		All GMS Ho	ospitals	Analysis A	rea	Volume G	Group	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	5A Value	Ratio	2 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total G	ross Patient Revenue									
Medicare	\$45,437,167	56.3%	48.2%	1.17	51.7%	1.09	47.8%	1.18	54.3%	1.04
Medical Assistance	\$7,466,815	9.3%	14.2%	0.65	12.2%	0.76	12.9%	0.72	10.4%	0.89
Commercial	\$25,799,685	32.0%	32.4%	0.99	31.5%	1.01	35.2%	0.91	32.8%	0.98
All Other	\$1,991,541	2.5%	5.2%	0.47	4.7%	0.53	4.2%	0.59	2.5%	0.99
Deductions as % of Total Gross	Patient Revenue									
Medicare	\$21,446,495	26.6%	37.1%	0.72	34.8%	0.76	28.9%	0.92	23.2%	1.15
Medical Assistance	\$5,373,373	6.7%	11.2%	0.60	8.8%	0.75	8.0%	0.83	7.0%	0.96
Commercial	\$7,147,403	8.9%	14.9%	0.59	10.5%	0.85	13.7%	0.65	8.4%	1.06
Charity Care	\$833,608	1.0%	0.7%	1.42	0.4%	2.74	0.6%	1.82	1.8%	0.58
Bad Debt	\$1,555,760	1.9%	0.8%	2.27	1.1%	1.69	0.8%	2.34	1.5%	1.27
All Other	\$833,764	1.0%	3.1%	0.33	3.0%	0.34	5.2%	0.20	1.1%	0.97
Total Deductions	\$37,190,403	46.1%	67.9%	0.68	58.7%	0.79	57.3%	0.80	42.9%	1.07
Other Revenue & Net Gains or										
Other Revenue as % of Total		0.2%	6.4%	0.03	4.2%	0.05	2.9%	0.08	0.2%	1.07
Net Gains/Losses as % of Ne	t Income	0.0%	11.1%	N/A	33.8%	N/A	7.9%	N/A	0.0%	N/A
Expenses as % of Total Expens										
Salary/Fringe Benefits	\$21,507,988	55.5%	41.6%	1.33	48.8%	1.14	41.9%	1.32	56.5%	0.98
Supplies & Services	\$16,065,429	41.5%	52.7%	0.79	46.5%	0.89	51.7%	0.80	40.3%	1.03
Capital Component	\$1,177,722	3.0%	5.7%	0.53	4.7%	0.65	6.4%	0.47	3.2%	0.95
Fiscal Statistics										
Operating Margin (%)		11.1%	6.4%	1.75	4.9%	2.28	12.9%	0.86	5.2%	2.15
Total Hospital Net Income (%)	)	11.1%	7.1%	1.57	7.2%	1.55	13.9%	0.80	5.2%	2.15
Return on Equity (%)		21.7%	3.1%	7.08	1.3%	16.59	1.2%	18.48	12.0%	1.80
Current Ratio		43.9	2.9	15.28	1.1	38.96	1.0	44.16	11.0	3.99
Days in Net Patient Accounts	Receivable	43.1	85.9	0.50	210.1	0.20	442.3	0.10	42.7	1.01
Average Payment Period		3.4	125.5	0.03	460.7	0.01	1183.6	0.00	9.1	0.37
Equity Financing (%)		69.2%	57.8%	1.20	38.6%	1.79	33.2%	2.08	69.6%	0.99
Long-Term Debt to Equity Rat	io	0.0	0.4	N/A	0.9	N/A	1.2	N/A	0.0	N/A
Times Interest Earned		3,562.0	12.0	296.02	22.9	155.21	46.5	76.55	2,444.3	1.46
Total Asset Turnover		1.9	0.4	4.56	0.2	10.98	0.1	23.28	2.3	0.84
Average Age of Plant (Years)		16.8	19.6	0.86	56.0	0.30	99.6	0.17	15.8	1.06
Increase (Decrease) Total Ne	t Patient Revenue	9.1%	3.9%	2.32	7.4%	1.23	20.1%	0.45	-4.9%	N/A
Outpatient Gross Revenue (%		84.0%	67.6%	1.24	76.6%	1.10	85.5%	0.98	85.1%	0.99
Net Revenue Statistics										
Inpatient Net Revenue per Dis	scharge	\$27,858	\$19,469	1.43	\$17.024	1.64	\$16,973	1.64	\$32,682	0.85
Inpatient Net Revenue per Da		\$2,963	\$3,859	0.77	\$3,633	0.82	\$3,576	0.83	\$2,397	1.24
Outpatient Net Revenue per \		\$588	\$875	0.67	\$979	0.60	\$948	0.62	\$592	0.99
Income Stater		;		ssets	75.5	;	•		d Balances	
Gross Patient Revenue (GPR)	\$80,695,208	Cash & Ca	sh Equivalents	33613	\$	∩ : Curre	ent Liabilities	ities & i uii		\$348,082
Less Deductions	\$37,190,403		Receivables		\$5,133,40		-Term Debt			\$0
Net Patient Revenue	\$43,504,805	Other Rece			\$22,73	, .	Liabilities		\$6	6,553,375
Plus Other Revenue	\$96,428	: Carci Nece	J. Vabios		ΨΖΖ,1 Ο		ototal			6,901,457
Total Revenue	\$43,601,233	Land Ruild	lings & Equipme	nt (Net)	\$7,043,53				Ψ	J,JU 1, <del>T</del> J1
Less Expenses	\$38,751,139	Other Asse		11. (1401)	\$10,201,28		stricted Fund Ba	alance	¢1.	5,499,503
Non-Operating Gains/Losses	\$0,731,139	Culci Asse			Ψ10,201,20		icted Fund Bala		ψι	\$59,665
Net Income	\$4,850,094	Total Asset	9		\$22,400,96		Liabilities & Fur		¢2′	2,400,960
NOTHIONIE	Ψ4,000,094	iolai Assel	3		ΨΔΖ, <del>1</del> 00,90	o iotai	LIADIIILIGS & FUI	IU Dalalice	ΨΖΔ	<u>-,<del>-</del></u> 00,300

### 016 Gundersen Boscobel Area Hospital and Clinics

205 Parker Street Boscobel, WI 53805 608-375-4112 Fiscal Year: 10/1 to 9/30

Type: GMS

Control:

Critical Access Hospital Other Not-For-Profit County: G Analysis Area: S

Grant Southern (1)

Volume Group: 2

		All GMS Ho	ospitals	Analysis	Area	Volume G	roup	FY 2023 vs	2022
				1		2			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	26.8%	61.5%	0.44	59.9%	0.45	19.5%	1.38	29.9%	0.90
Obstetrics	0.0%	41.1%	N/A	39.5%	N/A	12.6%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	66.9%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	26.8%	61.6%	0.43	61.8%	0.43	19.6%	1.36	16.2%	1.65
Average Census (Patients)									
Adult Medical-Surgical	1.3	24.9	0.05	26.8	0.05	2.6	0.52	1.2	1.12
Obstetrics	0.0	5.0	N/A	4.5	N/A	0.5	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	2.8	N/A	0.0	N/A	0.0	N/A
Total Hospital	1.3	44.9	0.03	55.6	0.02	2.9	0.46	1.3	1.03
Average Length of Stay (Days)									
Adult Medical-Surgical	3.2	4.5	0.71	4.5	0.71	3.6	0.89	3.0	1.08
Obstetrics	0.0	2.4	N/A	2.6	N/A	1.8	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	4.6	N/A	0.0	N/A	0.0	N/A
Total Hospital	3.9	4.9	0.79	5.1	0.76	3.2	1.19	3.1	1.25
Surgical Operations									
Inpatient	0	989	N/A	948	N/A	169	N/A	3	0.00
Outpatient	119	4,208	0.03	4,423	0.03	1,744	0.07	134	0.89
Inpatient as % of All Surgeries	0.0%	19.0%	N/A	17.6%	N/A	8.9%	N/A	2.2%	0.00
Outpatient Visits									
Non-Emergency Visits	40,071	131,799	0.30	185,542	0.22	28,500	1.41	33,350	1.20
Emergency Visits	5,033	16,822	0.30	18,373	0.27	5,439	0.93	5,023	1.00
Full-Time Equivalents (FTEs)									
Administrators	3.0	17.5	0.17	18.2	0.16	5.9	0.51	4.0	0.75
Nurses, Licensed	45.0	232.9	0.19	281.6	0.16	39.4	1.14	38.8	1.16
Ancillary Nursing Personnel	4.1	42.6	0.10	39.5	0.10	6.0	0.68	5.3	0.77
All Other Personnel	86.4	453.0	0.19	649.6	0.13	78.1	1.11	90.7	0.95
Total FTEs	138.5	746.0	0.19	989.0	0.14	129.4	1.07	138.8	1.00
FTEs per 100 Patient Census (Adjusted)									
Administrators	17.4	12.3	1.41	11.4	1.52	29.9	0.58	17.0	1.02
Nurses, Licensed	260.5	163.8	1.59	176.3	1.48	199.9	1.30	164.8	1.58
Ancillary Nursing Personnel	23.7	30.0	0.79	24.8	0.96	30.4	0.78	22.5	1.05
All Other Personnel	500.0	318.6	1.57	406.7	1.23	396.6	1.26	385.1	1.30
Total FTEs	801.6	524.6	1.53	619.1	1.29	656.8	1.22	589.4	1.36
Total Hospital:	Contract with:		Medi	care-certified Swing Beds:			Newborn	Nursery:	

Beds Set Up & Staffed 5
Discharges 127
Inpatient Days 489

Contract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

Yes Di In

Medicare-certified Swing Beds:Newborn Nursery:Average Beds Used4BassinetsDischarges49Total BirthsInpatient Days849Newborn Days

0

0

0

# 016 Gundersen Boscobel Area Hospital and Clinics

Boscobel, WI 53805

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	9/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	5	151	489	26.8%	1.3	3.2
Orthopedic	3	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	1	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	1	0	0	0	0.0%	0.0	0.0
Pediatric, acute	3	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	3	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0
Burn Care	3	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	3	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	F	-ull-Time	Part-Time	FTE
Administrators/Assistant Administrators	3	0	3.0	Surgical Personnel		0	3	1.1
Physicians & Dentists	1	0	1.0	Radiological Services Personnel		3	4	3.2
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		1	0	1.0
Dental Hygienists	0	0	0.0	Occupational Therapists		0	1	0.6
Registered Nurses	18	33	42.0	Occupational Therapy Assistants/Aides		0	1	8.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		2	2	3.6
Licensed Practical Nurses	0	1	0.0	Physical Therapy Assistants/Aides		2	0	2.0
Ancillary Nursing Personnel	0	12	4.1	Recreational Therapists		0	0	0.0
Physician Assistants	1	1	1.3	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	3	0	3.0	Psychologists		0	1	0.9
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	1	0.9
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		5	1	5.0
Health Info Mgmt-Administrators/Technicians	3	1	3.8	All Other Personnel		35	16	43.1
Pharmacy Personnel	3	1	3.9					
Clinical Laboratory Personnel	6	2	6.3	-	Total	94	81	138.5

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

### 016 Gundersen Boscobel Area Hospital and Clinics

<b>016 Gundersen Boscobel Area</b> Boscobel, WI 53805	Hospital and Clinics		All GMS Ho	enitale	Analysis Are	20	Volume G	roup	FY 2023 vs	2022
,			All GIVIS I IO	spitais	Alialysis Ali	<del>z</del> a	volume d	noup	F1 2023 VS	5. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	Value	Ratio	Value 2	Ratio	FY 2022	Ratio
Gross Revenue as % of Total										
Medicare	\$26,332,412	47.8%	48.2%	0.99	43.0%	1.11	47.8%	1.00	46.4%	1.03
Medical Assistance	\$9,552,534	17.3%	14.2%	1.22	12.2%	1.43	12.9%	1.35	17.0%	1.02
Commercial	\$16,641,147	30.2%	32.4%	0.93	35.7%	0.85	35.2%	0.86	30.3%	1.00
All Other	\$2,555,116:	4.6%	5.2%	0.89	9.2%	0.50	4.2%	1.10	6.2%	0.74
Deductions as % of Total Gro										
Medicare	\$12,361,520	22.4%	37.1%	0.61	33.3%	0.67	28.9%	0.78	20.0%	1.12
Medical Assistance	\$4,492,457	8.2%	11.2%	0.73	9.7%	0.84	8.0%	1.01	10.6%	0.77
Commercial	\$7,790,354	14.1%	14.9%	0.95	17.9%	0.79	13.7%	1.03	16.3%	0.87
Charity Care	\$427,558	0.8%	0.7%	1.06	0.6%	1.25	0.6%	1.37	0.5%	1.58
Bad Debt	\$491,862	0.9%	0.8%	1.05	0.9%	0.97	0.8%	1.08	1.8%	0.51
All Other	\$1,268,774	2.3%	3.1%	0.74	5.1%	0.45	5.2%	0.44	2.9%	0.81
Total Deductions	\$26,832,525	48.7%	67.9%	0.72	67.5%	0.72	57.3%	0.85	52.0%	0.94
Other Revenue & Net Gains of										
Other Revenue as % of Tota		0.7%	6.4%	0.11	3.6%	0.19	2.9%	0.24	5.0%	0.14
Net Gains/Losses as % of N		13.4%	11.1%	1.21	53.3%	0.25	7.9%	1.70	N/A	N/A
Expenses as % of Total Expe										
Salary/Fringe Benefits	\$12,188,861	48.7%	41.6%	1.17	45.0%	1.08	41.9%	1.16	56.8%	0.86
Supplies & Services	\$11,781,154;	47.1%	52.7%	0.89	48.7%	0.97	51.7%	0.91	38.9%	1.21
Capital Component	\$1,060,915	4.2%	5.7%	0.74	6.4%	0.66	6.4%	0.66	4.4%	0.97
Fiscal Statistics	ψ1,000,0101	<del></del>					<del>9.7</del> /9			
Operating Margin (%)		12.0%	6.4%	1.89	3.7%	3.21	12.9%	0.93	8.6%	1.40
Total Hospital Net Income (9	%)	13.6%	7.1%	1.92	7.7%	1.78	13.9%	0.98	5.2%	2.61
Return on Equity (%)	,,,,	11.4%	3.1%	3.74	3.8%	3.00	1.2%	9.77	4.5%	2.53
Current Ratio		13.1	2.9	4.56	3.0	4.32	1.0	13.19	12.4	1.06
Days in Net Patient Account	s Receivable	31.5	85.9	0.37	65.9	0.48	442.3	0.07	28.6	1.10
Average Payment Period	3 Necervable	30.7	125.5	0.24	98.2	0.40	1183.6	0.07	27.3	1.10
Equity Financing (%)		2.2%	57.8%	0.24	50.5%	0.04	33.2%	0.03	91.3%	0.02
Long-Term Debt to Equity R	otio	0.2	0.4	0.42	0.4	0.39	1.2	0.07	0.0	31.65
Times Interest Earned	allo	833.9	12.0	69.30	9.1	91.83	46.5	17.92	459.7	1.81
Total Asset Turnover		0.8	0.4	1.93	0.5	1.73	0.1	9.88	459.7 0.9	0.92
	.\	18.1	19.6	0.93	15.8	1.73	99.6			
Average Age of Plant (Years								0.18	16.9	1.07
Increase (Decrease) Total N		6.7%	3.9%	1.69	7.9%	0.84	20.1%	0.33	3.1%	2.16
Outpatient Gross Revenue (	(% of Iolai GPR)	93.9%	67.6%	1.39	64.7%	1.45	85.5%	1.10	94.6%	0.99
Net Revenue Statistics	Nia ala anno	<b>COT 040</b>	¢40.400	4.00	<b>004</b> 704	4.40	<b>640.070</b>	4.50	<b>#0.004</b>	0.00
Inpatient Net Revenue per I		\$25,848	\$19,469	1.33	\$21,761	1.19	\$16,973	1.52	\$8,604	3.00
Inpatient Net Revenue per D		\$3,795	\$3,859	0.98	\$4,214	0.90	\$3,576	1.06	\$1,297	2.93
Outpatient Net Revenue per	Visit	\$540	\$875	0.62	\$819	0.66	\$948	0.57	\$672	0.80
Income Stat				ssets		1		ities & Fun	d Balances	
Gross Patient Revenue (GPR)	\$55,081,207		sh Equivalents		\$14,287,756		ent Liabilities			2,026,637
Less Deductions	\$26,832,525		t Receivables		\$2,440,671	Long	-Term Debt			\$123,167
Net Patient Revenue	\$28,248,682	Other Rece	eivables		\$291,875	Othe	r Liabilities		\$31	1,546,381
Plus Other Revenue	\$198,698	i				Suk	ototal		\$33	3,696,185
Total Revenue	\$28,447,381	Land, Build	lings & Equipmer	nt (Net)	\$6,967,750					
Less Expenses	\$25,030,930	Other Asse		•	\$10,460,966	Unre	stricted Fund Ba	alance		\$752,833
Non-Operating Gains/Losses	\$527,197					Restr	ricted Fund Bala	ance		\$0
Net Income	\$3,943,648	Total Asset	S		\$34,449,018	Total	Liabilities & Fu	nd Balance	\$34	1,449,018
										•

### 017 Ascension SE Wisconsin - Elmbrook Campus

19333 West North Avenue Brookfield, WI 53045

Inpatient Days

16,769

Preferred Provider

Organization (PPO)

262-785-2000

Fiscal Year: 07/01 to 06/30 Type:

GMS

Control:

General Medical & Surgical Religious Organization

County: Analysis Area:

Waukesha Southeastern (2A)

Volume Group:

		All GMS H	ospitals	oitals Analysis Area 2A		Volume Group 5		FY 2023	vs. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	0.0%	61.5%	N/A	63.8%	N/A	54.8%	N/A	0.0%	N/A
Obstetrics	82.3%	41.1%	2.00	44.7%	0.06	34.5%	2.38	36.0%	2.29
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	99.9%	61.6%	1.62	63.4%	1.58	59.6%	1.68	91.1%	1.10
Average Census (Patients)									
Adult Medical-Surgical	0.0	24.9	N/A	22.9	N/A	15.8	N/A	0.0	N/A
Obstetrics	2.5	5.0	0.49	5.1	0.49	2.9	0.84	2.9	0.86
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	45.9	44.9	1.02	42.7	1.08	29.6	1.55	53.8	0.85
Average Length of Stay (Days)									
Adult Medical-Surgical	0.0	4.5	N/A	4.3	N/A	4.2	N/A	0.0	N/A
Obstetrics	2.1	2.4	0.89	2.3	0.92	2.3	0.93	2.3	0.93
Pediatrics	0.0	3.8	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	4.7	4.9	0.97	4.5	1.05	4.4	1.08	5.3	0.89
Surgical Operations									
Inpatient	1,188	989	1.20	1,038	1.14	409	2.90	1,331	0.89
Outpatient	4,714	4,208	1.12	4,019	1.17	2,735	1.72	4,944	0.95
Inpatient as % of All Surgeries	20.1%	19.0%	1.06	20.5%	0.98	13.0%	1.55	21.2%	0.95
Outpatient Visits					4.00				
Non-Emergency Visits	147,207	131,799	1.12	117,094	1.26	92,528	1.59	148,085	0.99
Emergency Visits	11,836	16,822	0.70	18,746	0.63	17,976	0.66	12,256	0.97
Full-Time Equivalents (FTEs)					4.04				
Administrators	19.0	17.5	1.09	14.2	1.34	12.7	1.49	19.0	1.00
Nurses, Licensed	194.6	232.9	0.84	188.0	1.04	137.2	1.42	179.8	1.08
Ancillary Nursing Personnel	24.3	42.6	0.57	37.4	0.65	29.9	0.81	24.8	0.98
All Other Personnel	202.1	453.0	0.45	333.2	0.61	239.1	0.85	229.9	0.88
Total FTEs	439.9	746.0	0.59	572.8	0.77	418.9	1.05	453.5	0.97
FTEs per 100 Patient Census (Adjus	sted)	40.0		40.4	4 4 7	40.0	4.00	44.0	4.00
Administrators	11.8	12.3	0.96	10.1	1.17	10.9	1.09	11.2	1.06
Nurses, Licensed	121.3	163.8	0.74	134.3	0.90	117.7	1.03	106.0	1.14
Ancillary Nursing Personnel	15.1	30.0	0.51	26.7	0.57	25.6	0.59	14.6	1.04
All Other Personnel	126.0	318.6	0.40	238.0	0.53	205.0	0.61	135.6	0.93
Total FTEs	274.4	524.6	0.52	409.2	0.67	359.2	0.76	267.4	1.03
Total Hospital:	Contract with:			care-certified S				orn Nursery:	
· · · · · · · · · · · · · · · · · · ·	Health Maintenance	Vaa		verage Beds Us	ed	0	Bassi		10
Discharges 3,55	59 Organization (HM0	J) 103	D	ischarges		0	Total	Births	352

Yes

Inpatient Days

0

Newborn Days

597

# 017 Ascension SE Wisconsin - Elmbrook Campus

Brookfield, WI 53045

Brookileid, Wi 55045	Level of	Beds Set Up & Staffed	Discharges &	Patient Days	Occupancy	Average Census	Average Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical					,	,	, ,
Adult Medical-Surgical, Acute	2	0	0	0	0.0%	0.0	0.0
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	1	5	125	1,638	89.8%	4.5	13.1
Hospice	4	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	3	0	0	0	0.0%	0.0	0.0
Obstetrics	1	3	420	901	82.3%	2.5	2.1
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	3	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	8	297	2,181	74.7%	6.0	7.3
Step-Down (Special Care)	1	30	2,717	12,049	110.0%	33.0	4.4
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Numbe	r Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Tim	ne Part-Time	FTE
Administrators/Assistant Administrators	19	0	19.0	Surgical Personnel	20	19	25.6
Physicians & Dentists	0	0	0.0	Radiological Services Personnel	29	16	36.4
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	8	8	11.9
Dental Hygienists	0	0	0.0	Occupational Therapists	3	11	5.1
Registered Nurses	128	123	190.7	Occupational Therapy Assistants/Aides	1	0	1.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists	5	6	5.7
Licensed Practical Nurses	2	1	2.0	Physical Therapy Assistants/Aides	0	2	0.6
Ancillary Nursing Personnel	16	55	24.3	Recreational Therapists	0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists	0	0	0.0
Nurse Practitioners	0	0	0.0	Psychologists	0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers	0	8	4.9
Clinical Nurse Specialists	1	1	1.9	All Other Health Professionals	35	15	41.4
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel	41	11	45.9
Pharmacy Personnel	8	9	13.6				
Clinical Laboratory Personnel	0	0	0.0	1	Fotal 324	292	439.9

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 017 Ascension SE Wisconsin - Elmbrook Campus

Brookfield, WI 53045			All GMS Hos	spitals	Analysis Are	a	Volume Gr	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	2A Value	Ratio	5 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$293,941,537	54.6%	48.2%	1.13	53.0%	1.03	51.3%	1.06	53.7%	1.02
Medical Assistance	\$52,059,580	9.7%	14.2%	0.68	11.4%	0.85	15.3%	0.63	9.2%	1.05
Commercial	\$176,580,476	32.8%	32.4%	1.01	32.8%	1.00	29.5%	1.11	33.5%	0.98
All Other	\$15,677,299	2.9%	5.2%	0.56	2.8%	1.04	3.8%	0.76	3.7%	0.79
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$226,394,856	42.1%	37.1%	1.13	43.5%	0.97	39.7%	1.06	41.0%	1.03
Medical Assistance	\$46,024,463	8.6%	11.2%	0.76	9.4%	0.91	12.1%	0.71	8.3%	1.03
Commercial	\$80,393,542	14.9%	14.9%	1.00	15.9%	0.94	13.1%	1.14	15.3%	0.98
Charity Care	\$2,447,948	0.5%	0.7%	0.62	0.8%	0.55	0.8%	0.56	0.9%	0.53
Bad Debt	\$4,059,754	0.8%	0.8%	0.89	0.9%	0.84	1.2%	0.64	1.2%	0.60
All Other	\$12,283,345	2.3%	3.1%	0.73	1.8%	1.30	2.2%	1.02	2.6%	0.86
Total Deductions	\$371,603,910	69.0%	67.9%	1.02	72.2%	0.96	69.2%	1.00	69.3%	1.00
Other Revenue & Net Gains o										
Other Revenue as % of Tota		0.4%	6.4%	0.06	4.3%	0.09	3.8%	0.10	0.8%	0.48
Net Gains/Losses as % of N		N/A	11.1%	N/A	N/A	N/A	15.2%	N/A	N/A	N/A
Expenses as % of Total Exper										
Salary/Fringe Benefits	\$47,981,308	30.1%	41.6%	0.72	38.8%	0.78	40.1%	0.75	33.1%	0.91
Supplies & Services	\$102,216,555	64.0%	52.7%	1.22	53.3%	1.20	54.4%	1.18	60.4%	1.06
Capital Component	\$9,442,466	5.9%	5.7%	1.03	7.9%	0.75	5.5%	1.08	6.4%	0.92
Fiscal Statistics							9.9./9			
Operating Margin (%)		4.6%	6.4%	0.72	9.2%	0.50	5.0%	0.92	5.2%	0.88
Total Hospital Net Income (%	<b>%</b> )	4.6%	7.1%	0.64	8.1%	0.56	5.8%	0.78	5.2%	0.88
Return on Equity (%)	· ,	5.6%	3.1%	1.82	4.9%	1.14	2.3%	2.41	6.1%	0.91
Current Ratio		4.5	2.9	1.58	12.4	0.37	2.8	1.62	4.2	1.07
Days in Net Patient Account	s Receivable	46.4	85.9	0.54	50.4	0.92	86.5	0.54	50.3	0.92
Average Payment Period	5 1 1000114210	24.3	125.5	0.19	31.3	0.78	128.9	0.19	27.2	0.89
Equity Financing (%)		79.2%	57.8%	1.37	85.9%	0.92	62.5%	1.27	78.8%	1.01
Long-Term Debt to Equity R	atio	0.0	0.4	N/A	0.1	N/A	0.3	N/A	0.0	N/A
Times Interest Earned	ano	0.0	12.0	N/A	8.8	N/A	12.9	N/A	0.0	N/A
Total Asset Turnover		1.2	0.4	2.86	0.6	2.01	0.4	3.10	1.2	1.04
Average Age of Plant (Years	e)	8.2	19.6	0.42	11.9	0.69	21.5	0.38	6.7	1.23
Increase (Decrease) Total N		-1.2%	3.9%	N/A	0.8%	N/A	0.2%	N/A	1.3%	N/A
Outpatient Gross Revenue (		71.5%	67.6%	1.06	68.7%	1.04	74.2%	0.96	68.3%	1.05
Net Revenue Statistics	70 OI 10tal OI 117							0.90.		
Inpatient Net Revenue per D	)ischarge	\$14,864	\$19,469	0.76	\$14,690	1.01	\$12,524	1.19	\$15,701	0.95
Inpatient Net Revenue per D		\$3,166	\$3,859	0.82	\$3,206	0.99	\$2,770	1.14	\$2,974	1.06
Outpatient Net Revenue per		\$741	\$875	0.85	\$746	0.99	\$766	0.97	\$730	1.00
		ψ/+1 :		-	Ψ/40	:		-		1.01
Income State		C 0 C-		sets	<b>#200 022</b>			ties & Fun	d Balances	0 400 444
Gross Patient Revenue (GPR)	\$538,258,892		sh Equivalents		\$209,022		nt Liabilities		\$10	0,139,411
Less Deductions	\$371,603,910		Receivables		\$21,208,458	,	Term Debt		<b>64</b>	\$0
Net Patient Revenue	\$166,654,982	Other Rece	eivables		\$425,178		Liabilities			3,278,442
Plus Other Revenue	\$671,791			4 (NI-4)	<b>#00 700 477</b>	Sub	total		\$28	3,417,853
Total Revenue	\$167,326,776		lings & Equipmer	ıt (Net)	\$88,706,477	i		1	<b>A</b> 400	2 000 000
Less Expenses	\$159,640,329	Other Asse	īS		\$26,128,719		stricted Fund Ba		\$108	3,260,000
Non-Operating Gains/Losses	-\$74,492				#400 CTT CT		icted Fund Balaı		<b>.</b>	\$0
Net Income	\$7,611,955	Total Asset	S		\$136,677,854	lotal	Liabilities & Fun	d Balance	\$136	5,677,853

# 018 Aurora Medical Center Burlington

252 McHenry Street Burlington, WI 53105 262-767-6000 Fiscal Year: Type: 01/01 to 12/31

GMS General Medical & Surgical County: Analysis Area:

Racine Southeastern (2A)

Volume Group: 5

			All GMS Ho	ospitals	Analysis <i>i</i> 2A	Area	Volume G 5	roup	FY 2023 v	s. 2022
Selected Utilization Statistics		FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)										
Adult Medical-Surgical		58.1%	61.5%	0.95	63.8%	0.91	54.8%	1.06	82.8%	0.70
Obstetrics		0.0%	41.1%	N/A	44.7%	N/A	34.5%	N/A	0.0%	N/A
Pediatrics		0.0%	67.0%	N/A	0.0%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital		60.7%	61.6%	0.99	63.4%	0.96	59.6%	1.02	82.7%	0.73
Average Census (Patients)										
Adult Medical-Surgical		19.2	24.9	0.77	22.9	0.84	15.8	1.21	19.0	1.01
Obstetrics		0.0	5.0	N/A	5.1	N/A	2.9	N/A	0.0	N/A
Pediatrics		0.0	1.7	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital		26.1	44.9	0.58	42.7	0.61	29.6	0.88	28.1	0.93
Average Length of Stay (Days)										
Adult Medical-Surgical		3.9	4.5	0.85	4.3	0.90	4.2	0.94	4.5	0.87
Obstetrics		0.0	2.4	N/A	2.3	N/A	2.3	N/A	0.0	N/A
Pediatrics		0.0	3.8	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital		4.3	4.9	0.89	4.5	0.96	4.4	0.99	4.8	0.89
Surgical Operations										
Inpatient		418	989	0.42	1,038	0.40	409	1.02	410	1.02
Outpatient		4,045	4,208	0.96	4,019	1.01	2,735	1.48	3,888	1.04
Inpatient as % of All Surgeries		9.4%	19.0%	0.49	20.5%	0.46	13.0%	0.72	9.5%	0.98
Outpatient Visits										
Non-Emergency Visits		89,334	131,799	0.68	117,094	0.76	92,528	0.97	85,612	1.04
Emergency Visits		14,396	16,822	0.86	18,746	0.77	17,976	0.80	13,787	1.04
Full-Time Equivalents (FTEs)										
Administrators		7.0	17.5	0.40	14.2	0.49	12.7	0.55	7.0	1.00
Nurses, Licensed		91.5	232.9	0.39	188.0	0.49	137.2	0.67	102.7	0.89
Ancillary Nursing Personnel		34.7	42.6	0.81	37.4	0.93	29.9	1.16	33.0	1.05
All Other Personnel		202.4	453.0	0.45	333.2	0.61	239.1	0.85	205.9	0.98
Total FTEs		335.5	746.0	0.45	572.8	0.59	418.9	0.80	348.5	0.96
FTEs per 100 Patient Census (A	djusted)									
Administrators		6.0	12.3	0.49	10.1	0.59	10.9	0.55	5.4	1.11
Nurses, Licensed		78.5	163.8	0.48	134.3	0.58	117.7	0.67	79.0	0.99
Ancillary Nursing Personnel		29.7	30.0	0.99	26.7	1.11	25.6	1.16	25.4	1.17
All Other Personnel		173.7	318.6	0.55	238.0	0.73	205.0	0.85	158.5	1.10
Total FTEs		287.9	524.6	0.55	409.2	0.70	359.2	0.80	268.4	1.07
Total Hospital:		Contract with:			care-certified Sv			Newborn	Nursery:	
Beds Set Up & Staffed	43	Health Maintenance			Average Beds Used				ssinets 0	
Discharges	2,211	Organization (HM0	O) Yes	D	ischarges		0	Total E	Births	0
	9,528	Preferred Provider	•	In	patient Days		0	Newbo	orn Days	0
•		i iciciied i iovidei	. Yes		-				-	

Yes

Organization (PPO)

# **018 Aurora Medical Center Burlington** Burlington, WI 53105

•		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	33	1,801	7,001	58.1%	19.2	3.9
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	2	0	51	124	0.0%	0.3	2.4
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	10	362	2,262	62.0%	6.2	6.2
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	2	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	2	0	12	141	0.0%	0.4	11.8

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	7	0	7.0	Surgical Personnel		1	0	1.0
Physicians & Dentists	12	13	13.7	Radiological Services Personnel		14	8	17.4
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		5	2	5.0
Dental Hygienists	0	0	0.0	Occupational Therapists		0	4	1.5
Registered Nurses	75	17	79.7	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		1	1	1.0
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		1	0	1.0
Ancillary Nursing Personnel	23	27	34.7	Recreational Therapists		0	0	0.0
Physician Assistants	4	1	4.5	Dietitians & Nutritionists		0	2	1.5
Nurse Practitioners	5	2	5.9	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	4	2	4.9	Social Workers		0	2	1.1
Clinical Nurse Specialists	1	0	1.0	All Other Health Professionals		21	6	22.0
Health Info Mgmt-Administrators/Technicians	5	1	5.8	All Other Personnel		74	31	88.0
Pharmacy Personnel	8	5	10.3					
Clinical Laboratory Personnel	15	11	20.4		Total	280	143	335.5

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

### 018 Aurora Medical Center Burlington

Burlington, WI 53105			All GMS Ho	spitals	Analysis Are	a	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	2A Value	Ratio	5 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total (	Gross Patient Revenue									
Medicare	\$270,097,694	56.4%	48.2%	1.17	53.0%	1.06	51.3%	1.10	56.4%	1.00
Medical Assistance	\$41,847,421	8.7%	14.2%	0.61	11.4%	0.77	15.3%	0.57	9.8%	0.89
Commercial	\$149,471,773	31.2%	32.4%	0.96	32.8%	0.95	29.5%	1.06	29.7%	1.05
All Other	\$17,594,650	3.7%	5.2%	0.70	2.8%	1.32	3.8%	0.96	4.1%	0.90
Deductions as % of Total Gros	ss Patient Revenue									
Medicare	\$225,832,237	47.1%	37.1%	1.27	43.5%	1.08	39.7%	1.19	46.5%	1.01
Medical Assistance	\$36,866,109	7.7%	11.2%	0.69	9.4%	0.82	12.1%	0.64	8.5%	0.90
Commercial	\$71,959,377	15.0%	14.9%	1.01	15.9%	0.95	13.1%	1.14	13.6%	1.10
Charity Care	\$5,083,877	1.1%	0.7%	1.45	0.8%	1.29	0.8%	1.30	1.0%	1.02
Bad Debt	\$3,997,054	0.8%	0.8%	0.98	0.9%	0.93	1.2%	0.70	0.9%	0.90
All Other	\$7,543,174	1.6%	3.1%	0.50	1.8%	0.90	2.2%	0.70	2.1%	0.76
Total Deductions	\$351,281,828	73.3%	67.9%	1.08	72.2%	1.02	69.2%	1.06	72.6%	1.01
Other Revenue & Net Gains or										
Other Revenue as % of Total		2.4%	6.4%	0.37	4.3%	0.56	3.8%	0.63	1.4%	1.77
Net Gains/Losses as % of Ne	et Income	N/A	11.1%	N/A	N/A	N/A	15.2%	N/A	0.2%	N/A
Expenses as % of Total Expen										
Salary/Fringe Benefits	\$39,827,964	39.5%	41.6%	0.95	38.8%	1.02	40.1%	0.99	38.5%	1.03
Supplies & Services	\$52,118,201	51.7%	52.7%	0.98	53.3%	0.97	54.4%	0.95	52.6%	0.98
Capital Component	\$8,858,577	8.8%	5.7%	1.53	7.9%	1.11	5.5%	1.60	8.9%	0.98
Fiscal Statistics						! ! ! !				
Operating Margin (%)		23.0%	6.4%	3.61	9.2%	2.51	5.0%	4.62	16.4%	1.40
Total Hospital Net Income (%	6)	23.0%	7.1%	3.23	8.1%	2.83	5.8%	3.95	16.4%	1.40
Return on Equity (%)	-,	7.3%	3.1%	2.38	4.9%	1.48	2.3%	3.14	4.8%	1.50
Current Ratio		36.2	2.9	12.61	12.4	2.93	2.8	12.94	32.3	1.12
Days in Net Patient Accounts	s Receivable	56.9	85.9	0.66	50.4	1.13	86.5	0.66	60.7	0.94
Average Payment Period		31.3	125.5	0.25	31.3	1.00	128.9	0.24	33.8	0.93
Equity Financing (%)		97.9%	57.8%	1.70	85.9%	1.14	62.5%	1.57	95.0%	1.03
Long-Term Debt to Equity Ra	atio	0.0	0.4	0.00	0.1	0.02	0.3	0.00	0.0	0.76
Times Interest Earned		16.3	12.0	1.35	8.8	1.84	12.9	1.26	10.5	1.55
Total Asset Turnover		0.3	0.4	0.74	0.6	0.52	0.4	0.80	0.3	1.08
Average Age of Plant (Years)	)	10.2	19.6	0.52	11.9	0.86	21.5	0.48	9.8	1.04
Increase (Decrease) Total Ne		7.5%	3.9%	1.90	0.8%	8.97	0.2%	39.21	2.9%	2.61
Outpatient Gross Revenue (		78.1%	67.6%	1.15	68.7%	1.14	74.2%	1.05	76.6%	1.02
Net Revenue Statistics	(4 9). 19(G) (4)									<del></del> .
Inpatient Net Revenue per D	ischarge	\$13,482	\$19,469	0.69	\$14,690	0.92	\$12,524	1.08	\$13,973	0.96
Inpatient Net Revenue per D		\$3,194	\$3,859	0.83	\$3,206	1.00	\$2,770	1.15	\$2,679	1.19
Outpatient Net Revenue per	•	\$983	\$875	1.12	\$746	1.32	\$766	1.28	\$937	1.05
Income State		;	*	sets	Ψιισ	;	*		d Balances	1.00
Gross Patient Revenue (GPR)	\$479,011,538	Cash & Ca	sh Equivalents	3513	\$267,718,822	Curre	nt Liabilities	ities & i uni		3,069,037
Less Deductions	\$351,281,828		Receivables		\$19,896,161	•	Term Debt			\$356,109
Net Patient Revenue	\$127,729,710	Other Rece			\$59,078	,	Liabilities		•	\$94,497
Plus Other Revenue	\$3,139,805	Suite Nece	, vabios		ΨΟΘ,ΟΤΟ		total		\$2	3,519,643
Total Revenue	\$130,869,514	: Land Build	ings & Equipmer	nt (Net)	\$121,145,692	Eup	total		φο	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
Less Expenses	\$100,804,742	Other Asse	•	(1401)	\$4,654,782	Unres	stricted Fund Ba	lance	\$404	,954,894
Non-Operating Gains/Losses	-\$6,350	Culci Asse			ψ <del>-1</del> ,00 <del>-1</del> ,102		icted Fund Bala		Ψ+04	\$0
Net Income	\$30,058,422	Total Asset	•		\$413,474,535		Liabilities & Fur		\$/13	3,474,537
INGLI HICOHIG	φ30,030,422	TOTAL ASSET	3		φ <del>4</del> 13,474,333	Total	LIADIIILIES & FUI	iu Daialice	φ413	, <del>4</del> 14,551

# 019 Ascension Calumet Hospital

614 Memorial Drive Chilton, WI 53014 920-849-2386

Inpatient Days

413

Preferred Provider

Organization (PPO)

Fiscal Year: Type:

Control:

07/01 to 06/30

Inpatient Days

747

Newborn Days

0

GMS Critical Access Hospital Religious Organization County: Analysis Area: Calumet Lake Winnebago (3)

Volume Group: 3

		All GMS H	ospitals	Analysis a	Area	Volume G	iroup	FY 2023 vs. 2022	
				3		3			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	9.4%	61.5%	0.15	60.2%	0.16	32.8%	0.29	15.8%	0.60
Obstetrics	0.0%	41.1%	N/A	34.1%	N/A	18.9%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	39.5%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	9.4%	61.6%	0.15	57.4%	0.16	35.7%	0.26	15.8%	0.60
Average Census (Patients)									
Adult Medical-Surgical	1.1	24.9	0.05	23.5	0.05	5.6	0.20	1.9	0.60
Obstetrics	0.0	5.0	N/A	4.7	N/A	0.8	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	0.5	N/A	0.0	N/A	0.0	N/A
Total Hospital	1.1	44.9	0.03	34.4	0.03	8.1	0.14	1.9	0.60
Average Length of Stay (Days)									
Adult Medical-Surgical	2.4	4.5	0.53	4.0	0.59	3.8	0.63	2.9	0.81
Obstetrics	0.0	2.4	N/A	2.4	N/A	2.1	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	3.3	N/A	0.0	N/A	0.0	N/A
Total Hospital	1.7	4.9	0.34	4.2	0.40	3.8	0.44	2.1	0.79
Surgical Operations									
Inpatient	27	989	0.03	966	0.03	135	0.20	26	1.04
Outpatient	1,068	4,208	0.25	5,983	0.18	1,616	0.66	1,075	0.99
Inpatient as % of All Surgeries	2.5%	19.0%	0.13	13.9%	0.18	7.7%	0.32	2.4%	1.04
Outpatient Visits									
Non-Emergency Visits	76,638	131,799	0.58	87,094	0.88	55,406	1.38	77,071	0.99
Emergency Visits	5,323	16,822	0.32	15,140	0.35	8,784	0.61	5,073	1.05
Full-Time Equivalents (FTEs)									
Administrators	2.0	17.5	0.11	11.2	0.18	10.8	0.18	3.0	0.67
Nurses, Licensed	31.8	232.9	0.14	165.8	0.19	65.3	0.49	29.2	1.09
Ancillary Nursing Personnel	5.0	42.6	0.12	14.8	0.34	8.4	0.59	1.0	5.00
All Other Personnel	44.6	453.0	0.10	252.7	0.18	151.7	0.29	52.5	0.85
Total FTEs	83.4	746.0	0.11	444.5	0.19	236.3	0.35	85.7	0.97
FTEs per 100 Patient Census (Adjus					2.22		0.00		
Administrators	8.1	12.3	0.66	9.5	0.86	21.5	0.38	10.8	0.75
Nurses, Licensed	129.3	163.8	0.79	140.0	0.92	129.7	1.00	105.4	1.23
Ancillary Nursing Personnel	20.3	30.0	0.68	12.5	1.63	16.8	1.21	3.6	5.63
All Other Personnel	181.6	318.6	0.57	213.4	0.85	301.4	0.60	189.6	0.96
Total FTEs	339.3	524.6	0.65	375.4	0.90	469.3	0.72	309.4	1.10
Total Hospital:	Contract with:		Medicare-certified Swing Beds:				Newborn Nursery:		_
•	2 Health Maintenance	Voo		verage Beds Us	ed	2	Bassi		0
Discharges 24	•	0)	D	ischarges		65	Total		0

Yes

# **019 Ascension Calumet Hospital** Chilton, WI 53014

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	12	172	413	9.4%	1.1	2.4
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	5	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	2	0	0	0	0.0%	0.0	0.0
Pediatric, acute	3	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	3	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0
Burn Care	3	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	F	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	2	0	2.0	Surgical Personnel		1	2	2.5
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		6	4	7.9
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		1	0	1.0
Dental Hygienists	0	0	0.0	Occupational Therapists		1	1	1.5
Registered Nurses	20	16	27.8	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		3	0	3.0
Licensed Practical Nurses	4	0	4.0	Physical Therapy Assistants/Aides		1	0	1.0
Ancillary Nursing Personnel	5	9	5.0	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	1	0.5
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		4	2	4.4
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		7	3	9.1
Pharmacy Personnel	1	0	1.0					
Clinical Laboratory Personnel	0	0	0.0		Total	67	40	83.4

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

### 019 Ascension Calumet Hospital

Chilton, WI 53014			All GMS Ho	spitals	Analysis Are	ea	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	3 Value	Ratio	3 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$39,202,493	58.3%	48.2%	1.21	49.9%	1.17	50.4%	1.16	54.6%	1.07
Medical Assistance	\$6,330,164	9.4%	14.2%	0.66	11.2%	0.84	11.9%	0.79	8.9%	1.06
Commercial	\$20,131,678	29.9%	32.4%	0.92	35.7%	0.84	34.9%	0.86	32.9%	0.91
All Other	\$1,618,695	2.4%	5.2%	0.46	3.1%	0.76	2.7%	0.88	3.6%	0.66
Deductions as % of Total Gros	ss Patient Revenue									
Medicare	\$20,824,182	31.0%	37.1%	0.83	36.8%	0.84	34.8%	0.89	27.1%	1.14
Medical Assistance	\$4,181,082	6.2%	11.2%	0.56	8.8%	0.71	8.4%	0.74	6.7%	0.93
Commercial	\$6,030,857	9.0%	14.9%	0.60	16.3%	0.55	13.4%	0.67	9.5%	0.95
Charity Care	\$687,888	1.0%	0.7%	1.40	0.8%	1.32	0.7%	1.48	1.0%	1.06
Bad Debt	\$1,318,465	2.0%	0.8%	2.31	0.7%	2.64	1.0%	2.04	2.1%	0.96
All Other	\$1,805,793	2.7%	3.1%	0.86	1.8%	1.50	1.9%	1.45	3.3%	0.81
Total Deductions	\$34,848,267	51.8%	67.9%	0.76	65.2%	0.79	60.1%	0.86	49.6%	1.04
Other Revenue & Net Gains of										
Other Revenue as % of Tota		1.8%	6.4%	0.28	2.4%	0.74	3.7%	0.49	2.2%	0.83
Net Gains/Losses as % of N	et Income	2.0%	11.1%	0.18	16.2%	0.12	21.8%	0.09	14.0%	0.14
Expenses as % of Total Exper										
Salary/Fringe Benefits	\$9,102,204	29.6%	41.6%	0.71	38.2%	0.77	46.1%	0.64	31.8%	0.93
Supplies & Services	\$20,289,324	66.0%	52.7%	1.25	56.2%	1.17	46.6%	1.42	63.4%	1.04
Capital Component	\$1,372,023	4.5%	5.7%	0.78	5.6%	0.79	7.3%	0.61	4.8%	0.94
Fiscal Statistics										
Operating Margin (%)		6.9%	6.4%	1.08	11.1%	0.62	8.5%	0.80	14.2%	0.49
Total Hospital Net Income (%	<u>(a)</u>	7.0%	7.1%	0.98	13.0%	0.54	10.7%	0.66	16.1%	0.43
Return on Equity (%)	,	9.7%	3.1%	3.16	9.2%	1.05	2.9%	3.35	28.8%	0.33
Current Ratio		5.8	2.9	2.01	27.3	0.21	1.7	3.35	3.0	1.89
Days in Net Patient Accounts	s Receivable	53.2	85.9	0.62	50.2	1.06	136.5	0.39	49.0	1.08
Average Payment Period		23.4	125.5	0.19	13.9	1.68	286.0	0.08	26.4	0.89
Equity Financing (%)		57.9%	57.8%	1.00	94.3%	0.61	49.5%	1.17	72.6%	0.80
Long-Term Debt to Equity Ra	atio	0.0	0.4	N/A	0.0	N/A	0.6	N/A	0.0	N/A
Times Interest Earned	4110	0.0	12.0	N/A	761.1	N/A	15.7	N/A	0.0	N/A
Total Asset Turnover		1.4	0.4	3.23	0.7	1.98	0.3	5.23	1.8	0.79
Average Age of Plant (Years	)	9.9	19.6	0.50	8.8	1.12	26.1	0.38	8.9	1.11
Increase (Decrease) Total N		-6.7%	3.9%	N/A	5.6%	N/A	9.7%	N/A	5.9%	N/A
Outpatient Gross Revenue (		94.9%	67.6%	1.40	71.7%	1.32	84.3%	1.13	92.9%	1.02
Net Revenue Statistics	70 01.19191 01.17					<del></del>			97:979	
Inpatient Net Revenue per D	ischarge	\$10,663	\$19,469	0.55	\$13,116	0.81	\$14,823	0.72	\$11,981	0.89
Inpatient Net Revenue per D		\$2,501	\$3,859	0.65	\$3,156	0.79	\$3,524	0.71	\$2,873	0.87
Outpatient Net Revenue per		\$369	\$875	0.42	\$911	0.41	\$832	0.44	\$379	0.97
Income State		;	*	sets	φστι	;	· · · · · · · · · · · · · · · · · · ·		d Balances	0.01
Gross Patient Revenue (GPR)	\$67,283,032	Cash & Ca	sh Equivalents	3613	\$1,824	Curre	nt Liabilities	ities a i uii		,893,779
Less Deductions	\$34,848,267		t Receivables		\$4,727,361		Term Debt		Ψ	\$0 \$0
Net Patient Revenue	\$32,434,765	Other Rece			\$85,289	, .	· Liabilities		\$2	3,186,656
Plus Other Revenue	\$596,254	Carci Nece	J. V G D I C G		Ψ00,209		ototal			),080,435
Total Revenue	\$33,031,020	Land Ruild	lings & Equipmer	nt (Net)	\$13,019,143	Cur	, Colui		φι	,, <del>,,,,,,,,</del> ,,,,
Less Expenses	\$30,763,551	Other Asse		(1401)	\$6,104,867	Unres	stricted Fund Ba	lance	¢13	3,858,049
Non-Operating Gains/Losses	\$45,162	The second secon	,,,,		ψυ, 104,007		icted Fund Bala		φι	5,030,049 \$0
Net Income	\$2,312,633		·c		\$23,938,484		Liabilities & Fun		\$23	3,938,484
INCLINCOME	۵۵٫۵۱۷٫۵۵۶	TOTAL ASSET	.5		φ23,930,464	iolal	LIADIIILIES & FUI	iu Daialice	φΖο	,930,404

020 St Joseph's Hospital 2661 County Highway I Chippewa Falls, WI 54729

1,846

10,099

Preferred Provider

Organization (HMO)

Organization (PPO)

715-717-7200

Discharges .

Inpatient Days

Fiscal Year: Type:

Control:

07/01 to 06/30

GMS General Medical & Surgical

Religious Organization

County: Analysis Area: Chippewa

Total Births

Newborn Days

0

0

0

0

West Central (5A)

Volume Group:

		All GMS H	ospitals	Analysis 5A	Area	Volume G	Group	FY 2023 v	s. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	69.6%	61.5%	1.13	56.8%	1.23	42.9%	1.62	35.1%	1.98
Obstetrics	0.0%	41.1%	N/A	34.7%	N/A	20.5%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	52.2%	61.6%	0.85	54.3%	0.96	39.2%	1.33	50.4%	1.04
Average Census (Patients)									
Adult Medical-Surgical	13.2	24.9	0.53	12.6	1.05	9.2	1.43	6.7	1.98
Obstetrics	0.0	5.0	N/A	2.6	N/A	1.1	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	27.7	44.9	0.62	18.5	1.49	12.6	2.20	28.7	0.96
Average Length of Stay (Days)									
Adult Medical-Surgical	7.8	4.5	1.72	4.3	1.82	3.7	2.09	3.7	2.12
Obstetrics	0.0	2.4	N/A	2.3	N/A	2.0	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	0.0	N/A	2.0	N/A	0.0	N/A
Total Hospital	5.5	4.9	1.13	4.4	1.24	3.8	1.45	5.3	1.03
Surgical Operations									
Inpatient	20	989	0.02	358	0.06	224	0.09	36	0.56
Outpatient	669	4,208	0.16	2,715	0.25	2,033	0.33	655	1.02
Inpatient as % of All Surgeries	2.9%	19.0%	0.15	11.6%	0.25	9.9%	0.29	5.2%	0.56
Outpatient Visits									
Non-Emergency Visits	32,623	131,799	0.25	80,185	0.41	77,115	0.42	33,718	0.97
Emergency Visits	9,493	16,822	0.56	8,854	1.07	11,550	0.82	9,437	1.01
Full-Time Equivalents (FTEs)									
Administrators	10.5	17.5	0.60	10.4	1.01	10.6	0.99	9.8	1.07
Nurses, Licensed	78.2	232.9	0.34	132.4	0.59	97.4	0.80	78.8	0.99
Ancillary Nursing Personnel	8.2	42.6	0.19	20.9	0.39	15.0	0.55	12.5	0.66
All Other Personnel	110.1	453.0	0.24	273.9	0.40	210.0	0.52	107.4	1.02
Total FTEs	206.9	746.0	0.28	437.6	0.47	333.0	0.62	208.5	0.99
FTEs per 100 Patient Census (Adjusted)									
Administrators	8.3	12.3	0.68	13.2	0.63	15.0	0.56	8.8	0.94
Nurses, Licensed	62.4	163.8	0.38	167.9	0.37	138.1	0.45	71.2	0.88
Ancillary Nursing Personnel	6.5	30.0	0.22	26.5	0.25	21.2	0.31	11.3	0.58
All Other Personnel	87.8	318.6	0.28	347.5	0.25	297.9	0.29	97.1	0.91
Total FTEs	165.1	524.6	0.31	555.1	0.30	472.2	0.35	188.4	0.88
Total Hospital:	Contract with:		Medicare-certified Swing Beds: Newborn			Nursery:			
Beds Set Up & Staffed 53	Health Maintenance	е ,,		verage Beds Us		0	Bassi		0
·		Yes	_			_			_

Yes

Yes

Discharges

Inpatient Days

# **020 St Joseph's Hospital** Chippewa Falls, WI 54729

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	19	617	4,828	69.6%	13.2	7.8
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	5	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	1	34	1,229	5,271	42.5%	14.4	4.3
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	2	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	8	8	10.5	Surgical Personnel		0	3	1.9
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		0	13	8.2
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		4	2	4.8
Dental Hygienists	0	0	0.0	Occupational Therapists		4	5	6.4
Registered Nurses	43	51	76.5	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		10	7	13.3
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		0	2	1.7
Ancillary Nursing Personnel	2	12	8.2	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		1	1	1.1
Nurse Practitioners	0	3	1.7	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		2	1	2.3
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		18	14	25.1
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		24	9	29.4
Pharmacy Personnel	4	5	6.7					
Clinical Laboratory Personnel	5	3	7.2		Total	125	147	206.9

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

020	St	Jose	eph's	Hospita	ı
-----	----	------	-------	---------	---

Chippewa Falls, WI 54729			All GMS Ho	spitals	Analysis Are	ea	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	5A Value	Ratio	4 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total (	Gross Patient Revenue									
Medicare	\$51,887,789	44.8%	48.2%	0.93	51.7%	0.87	47.9%	0.94	44.2%	1.01
Medical Assistance	\$27,891,678	24.1%	14.2%	1.70	12.2%	1.98	13.8%	1.74	21.1%	1.14
Commercial	\$27,889,193	24.1%	32.4%	0.74	31.5%	0.76	33.5%	0.72	25.9%	0.93
All Other	\$8,096,383	7.0%	5.2%	1.34	4.7%	1.50	4.8%	1.47	8.8%	0.80
<b>Deductions as % of Total Gros</b>	s Patient Revenue									
Medicare	\$34,581,834	29.9%	37.1%	0.81	34.8%	0.86	33.7%	0.89	28.6%	1.05
Medical Assistance	\$18,615,313	16.1%	11.2%	1.44	8.8%	1.82	10.5%	1.53	13.7%	1.17
Commercial	\$10,028,101	8.7%	14.9%	0.58	10.5%	0.83	14.1%	0.61	8.7%	1.00
Charity Care	\$198,643	0.2%	0.7%	0.24	0.4%	0.46	0.6%	0.28	0.7%	0.24
Bad Debt	\$1,736,214	1.5%	0.8%	1.77	1.1%	1.31	1.0%	1.45	1.1%	1.34
All Other	\$5,951,785	5.1%	3.1%	1.64	3.0%	1.69	2.9%	1.76	6.4%	0.80
Total Deductions	\$71,111,890	61.4%	67.9%	0.90	58.7%	1.05	62.8%	0.98	59.3%	1.04
Other Revenue & Net Gains or										
Other Revenue as % of Total		3.6%	6.4%	0.57	4.2%	0.87	6.2%	0.58	5.0%	0.74
Net Gains/Losses as % of Ne	et Income	67.7%	11.1%	6.11	33.8%	2.00	28.7%	2.36	142.2%	0.48
Expenses as % of Total Expen										
Salary/Fringe Benefits	\$17,014,221	38.5%	41.6%	0.93	48.8%	0.79	47.2%	0.82	39.8%	0.97
Supplies & Services	\$23,485,229	53.1%	52.7%	1.01	46.5%	1.14	46.1%	1.15	52.4%	1.01
Capital Component	\$3,730,242	8.4%	5.7%	1.47	4.7%	1.80	6.7%	1.26	7.8%	1.08
Fiscal Statistics						137. 7				
Operating Margin (%)		4.6%	6.4%	0.72	4.9%	0.94	6.7%	0.68	5.5%	0.83
Total Hospital Net Income (%	))	12.9%	7.1%	1.81	7.2%	1.79	9.1%	1.41	-16.0%	N/A
Return on Equity (%)	,	4.4%	3.1%	1.44	1.3%	3.37	4.6%	0.96	-4.2%	N/A
Current Ratio		1.4	2.9	0.49	1.1	1.25	14.3	0.10	0.9	1.62
Days in Net Patient Accounts	Receivable	48.0	85.9	0.56	210.1	0.23	49.3	0.97	48.0	1.00
Average Payment Period		56.8	125.5	0.45	460.7	0.12	35.0	1.62	87.8	0.65
Equity Financing (%)		88.8%	57.8%	1.54	38.6%	2.30	57.4%	1.55	85.5%	1.04
Long-Term Debt to Equity Ra	ntio	0.1	0.4	0.19	0.9	0.08	0.1	0.58	0.1	0.87
Times Interest Earned		33.0	12.0	2.75	22.9	1.44	16.7	1.98	-41.0	N/A
Total Asset Turnover		0.3	0.4	0.73	0.2	1.76	0.5	0.63	0.3	0.96
Average Age of Plant (Years)	1	23.4	19.6	1.20	56.0	0.42	11.3	2.08	20.8	1.12
Increase (Decrease) Total Ne		-1.6%	3.9%	N/A	7.4%	N/A	3.0%	N/A	3.9%	N/A
Outpatient Gross Revenue (9		78.0%	67.6%	1.15	76.6%	1.02	82.2%	0.95	74.0%	1.05
Net Revenue Statistics								9.99		
Inpatient Net Revenue per Di	ischarge	\$6,586	\$19,469	0.34	\$17.024	0.39	\$12,086	0.54	\$7,275	0.91
Inpatient Net Revenue per Da	•	\$1,207	\$3,859	0.31	\$3,633	0.33	\$3,093	0.39	\$1,371	0.88
Outpatient Net Revenue per	•	\$813	\$875	0.93	\$979	0.83	\$740	1.10	\$747	1.09
Income State		;	*	ssets	ΨΟΙΟ	;	<u> </u>		d Balances	1.00
Gross Patient Revenue (GPR)	\$115,765,042	Cash & Ca	sh Equivalents		\$235,268	Curre	ent Liabilities			5,541,976
Less Deductions	\$71,111,890		Receivables		\$5,870,312		-Term Debt			,838,473
Net Patient Revenue	\$44,653,152	Other Rece			\$701,660	,	Liabilities			\$204,808
Plus Other Revenue	\$1,690,439	;			Ţ. J.,JOO		ototal			5,585,257
Total Revenue	\$46,343,592	Land Build	lings & Equipmer	nt (Net)	\$21,517,795				Ψισ	,,500,201
Less Expenses	\$44,229,692	Other Asse		( ,	\$120,164,365	Unre	stricted Fund Ba	lance	\$131	,904,142
Non-Operating Gains/Losses	\$4,421,639	2.1017.000	·- <del>-</del>		Ψ.20,101,000		icted Fund Bala		Ψίσι	\$0
Net Income	\$6,535,539	Total Asset	S		\$148,489,400		Liabilities & Fun		\$148	3,489,399
Not Income	ψ0,000,009	TOTAL MOSEL			Ψ170,400,400	iolai	LIADIIIIICS & I'UII	id Dalailice	ψ1 <del>4</del> 0	, <del>, 1</del> 03,333

### 022 Prairie Ridge Health

1515 Park Avenue Columbus, WI 53925 920-623-2200

Total FTEs

Total FTEs

Nurses, Licensed

All Other Personnel

**Ancillary Nursing Personnel** 

FTEs per 100 Patient Census (Adjusted) Administrators Fiscal Year: Type:

Control:

10/01 to 09/30 GMS County: Analysis Area: Volume Group: Columbia Southern (1)

3

Critical Access Hospital Other Not-For-Profit

		All GMS Hospitals		Analysis Area 1		Volume Group 3		FY 2023 vs. 2022	
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	42.7%	61.5%	0.69	59.9%	0.71	32.8%	1.30	54.2%	0.79
Obstetrics	21.6%	41.1%	0.53	39.5%	0.02	18.9%	1.14	21.9%	0.99
Pediatrics	0.0%	67.0%	N/A	66.9%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	31.2%	61.6%	0.51	61.8%	0.50	35.7%	0.87	39.1%	0.80
Average Census (Patients)									
Adult Medical-Surgical	6.0	24.9	0.24	26.8	0.22	5.6	1.07	7.6	0.79
Obstetrics	0.9	5.0	0.17	4.5	0.19	8.0	1.05	0.9	0.99
Pediatrics	0.0	1.7	N/A	2.8	N/A	0.0	N/A	0.0	N/A
Total Hospital	7.8	44.9	0.17	55.6	0.14	8.1	0.97	9.8	0.80
Average Length of Stay (Days)									
Adult Medical-Surgical	4.2	4.5	0.93	4.5	0.93	3.8	1.12	4.7	0.90
Obstetrics	2.2	2.4	0.91	2.6	0.86	2.1	1.06	2.3	0.98
Pediatrics	0.0	3.8	N/A	4.6	N/A	0.0	N/A	0.0	N/A
Total Hospital	3.5	4.9	0.73	5.1	0.70	3.8	0.93	3.6	0.99
Surgical Operations									
Inpatient	169	989	0.17	948	0.18	135	1.26	345	0.49
Outpatient	704	4,208	0.17	4,423	0.16	1,616	0.44	906	0.78
Inpatient as % of All Surgeries	19.4%	19.0%	1.02	17.6%	1.10	7.7%	2.52	27.6%	0.70
Outpatient Visits									
Non-Emergency Visits	78,793	131,799	0.60	185,542	0.42	55,406	1.42	74,185	1.06
Emergency Visits	5,499	16,822	0.33	18,373	0.30	8,784	0.63	5,129	1.07
Full-Time Equivalents (FTEs)									
Administrators	13.0	17.5	0.74	18.2	0.71	10.8	1.20	10.0	1.30
Nurses, Licensed	78.8	232.9	0.34	281.6	0.28	65.3	1.21	73.4	1.07
Ancillary Nursing Personnel	8.7	42.6	0.20	39.5	0.22	8.4	1.03	6.8	1.28
All Other Personnel	205.0	453.0	0.45	649.6	0.32	151.7	1.35	193.4	1.06

Total Hospital:		Contract with:		Medicare-certified Swing Beds:		Newborn Nursery:	
Beds Set Up & Staffed	25	Health Maintenance		Average Beds Used	0	Bassinets	4
Discharges	806	Organization (HMO)	Yes	Discharges	0	Total Births	138
Inpatient Days	2,844	Preferred Provider Organization (PPO)	Yes	Inpatient Days	0	Newborn Days	259

0.41

2.00

0.91

0.55

1.22

1.10

989.0

11.4

176.3

24.8

406.7

619.1

0.31

2.15

0.84

0.66

0.95

0.93

236.3

21.5

129.7

16.8

301.4

469.3

1.29

1.14

1.15

0.98

1.29

1.23

283.6

22.7

166.6

439.0

643.8

15.5

1.08

1.08

0.89

1.06

0.88

0.90

746.0

12.3

163.8

30.0

318.6

524.6

305.5

24.6

148.9

16.4

387.5

577.4

# **022 Prairie Ridge Health** Columbus, WI 53925

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	09/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	14	515	2,180	42.7%	6.0	4.2
Orthopedic	1	3	41	47	4.3%	0.1	1.1
Rehabilitation & Physical Medicine	5	0	0	0	0.0%	0.0	0.0
Hospice	5	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	5	0	0	0	0.0%	0.0	0.0
Obstetrics	1	4	143	316	21.6%	0.9	2.2
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	2	0	0	0	0.0%	0.0	0.0
Burn Care	2	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	4	107	301	20.6%	8.0	2.8
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	13	0	13.0	Surgical Personnel		3	1	3.7
Physicians & Dentists	9	3	11.6	Radiological Services Personnel		6	10	11.6
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		0	6	3.3
Dental Hygienists	0	0	0.0	Occupational Therapists		0	2	1.8
Registered Nurses	29	66	68.3	Occupational Therapy Assistants/Aides		0	1	0.6
Certified Nurse Midwives	0	0	0.0	Physical Therapists		7	7	13.1
Licensed Practical Nurses	5	2	5.8	Physical Therapy Assistants/Aides		0	2	1.4
Ancillary Nursing Personnel	4	7	8.7	Recreational Therapists		0	0	0.0
Physician Assistants	3	0	3.0	Dietitians & Nutritionists		4	3	5.9
Nurse Practitioners	4	1	4.7	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		2	2	3.8
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		23	7	27.8
Health Info Mgmt-Administrators/Technicians	3	1	3.5	All Other Personnel		48	64	92.3
Pharmacy Personnel	2	4	3.5					
Clinical Laboratory Personnel	5	5	8.2		Total	179	195	305.5

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

### 022 Prairie Ridge Health

Columbus, WI 53925			All GMS Hos	spitals	Analysis Are	a	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	1 Value	Ratio	3 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$73,464,599	44.1%	48.2%	0.91	43.0%	1.03	50.4%	0.87	45.0%	0.98
Medical Assistance	\$18,355,756	11.0%	14.2%	0.77	12.2%	0.91	11.9%	0.92	9.8%	1.13
Commercial	\$71,838,121	43.1%	32.4%	1.33	35.7%	1.21	34.9%	1.23	43.3%	0.99
All Other	\$3,070,714	1.8%	5.2%	0.35	9.2%	0.20	2.7%	0.67	1.9%	0.98
Deductions as % of Total Gros	ss Patient Revenue									
Medicare	\$46,369,163	27.8%	37.1%	0.75	33.3%	0.84	34.8%	0.80	28.4%	0.98
Medical Assistance	\$14,501,600	8.7%	11.2%	0.78	9.7%	0.89	8.4%	1.03	7.4%	1.17
Commercial	\$28,508,939	17.1%	14.9%	1.15	17.9%	0.96	13.4%	1.28	17.0%	1.01
Charity Care	\$885,717	0.5%	0.7%	0.73	0.6%	0.86	0.7%	0.77	0.6%	0.95
Bad Debt	\$1,651,567	1.0%	0.8%	1.17	0.9%	1.08	1.0%	1.03	0.7%	1.38
All Other	\$5,229,468	3.1%	3.1%	1.00	5.1%	0.62	1.9%	1.69	2.5%	1.25
Total Deductions	\$97,146,454	58.3%	67.9%	0.86	67.5%	0.86	60.1%	0.97	56.5%	1.03
Other Revenue & Net Gains or	r Losses									
Other Revenue as % of Tota	l Revenue	3.6%	6.4%	0.56	3.6%	0.99	3.7%	0.98	3.1%	1.16
Net Gains/Losses as % of N	et Income	35.3%	11.1%	3.19	53.3%	0.66	21.8%	1.62	N/A	N/A
Expenses as % of Total Expen	1Ses									
Salary/Fringe Benefits	\$37,104,903	55.5%	41.6%	1.34	45.0%	1.24	46.1%	1.20	53.2%	1.04
Supplies & Services	\$23,926,122	35.8%	52.7%	0.68	48.7%	0.74	46.6%	0.77	38.1%	0.94
Capital Component	\$5,799,117	8.7%	5.7%	1.51	6.4%	1.36	7.3%	1.19	8.7%	1.00
Fiscal Statistics										
Operating Margin (%)		7.4%	6.4%	1.16	3.7%	1.98	8.5%	0.87	14.0%	0.53
Total Hospital Net Income (%	6)	11.0%	7.1%	1.55	7.7%	1.44	10.7%	1.03	9.6%	1.15
Return on Equity (%)		6.8%	3.1%	2.22	3.8%	1.78	2.9%	2.35	5.8%	1.17
Current Ratio		4.1	2.9	1.41	3.0	1.34	1.7	2.36	4.4	0.91
Days in Net Patient Accounts	s Receivable	57.7	85.9	0.67	65.9	0.87	136.5	0.42	58.8	0.98
Average Payment Period		58.7	125.5	0.47	98.2	0.60	286.0	0.21	65.0	0.90
Equity Financing (%)		76.5%	57.8%	1.32	50.5%	1.51	49.5%	1.54	73.7%	1.04
Long-Term Debt to Equity Ra	atio	0.2	0.4	0.50	0.4	0.47	0.6	0.32	0.2	0.85
Times Interest Earned		13.0	12.0	1.08	9.1	1.43	15.7	0.83	10.6	1.22
Total Asset Turnover		0.6	0.4	1.39	0.5	1.24	0.3	2.25	0.6	0.93
Average Age of Plant (Years	)	11.0	19.6	0.56	15.8	0.69	26.1	0.42	10.4	1.06
Increase (Decrease) Total No	et Patient Revenue	-1.8%	3.9%	N/A	7.9%	N/A	9.7%	N/A	11.2%	N/A
Outpatient Gross Revenue (	% of Total GPR)	85.1%	67.6%	1.26	64.7%	1.31	84.3%	1.01	77.7%	1.09
Net Revenue Statistics										
Inpatient Net Revenue per D	ischarge	\$19,980	\$19,469	1.03	\$21,761	0.92	\$14,823	1.35	\$20,700	0.97
Inpatient Net Revenue per D	ay	\$5,578	\$3,859	1.45	\$4,214	1.32	\$3,524	1.58	\$5,727	0.97
Outpatient Net Revenue per	Visit	\$654	\$875	0.75	\$819	0.80	\$832	0.79	\$646	1.01
Income State	ement		As	sets		:	Liabili	ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$166,729,190	Cash & Ca	sh Equivalents		\$11,180,288	Curre	nt Liabilities		\$10	0,057,118
Less Deductions	\$97,146,454		t Receivables		\$10,990,780	Long-	Term Debt			3,405,480
Net Patient Revenue	\$69,582,736	Other Rece	eivables		\$1,733,991	Other	· Liabilities			\$182,151
Plus Other Revenue	\$2,595,473	3				Sub	ototal		\$28	3,644,749
Total Revenue	\$72,178,209	Land, Build	lings & Equipmer	nt (Net)	\$48,202,323	1				
Less Expenses	\$66,830,142	Other Asse	ets	•	\$49,821,924	Unres	stricted Fund Ba	lance	\$93	3,284,557
Non-Operating Gains/Losses	\$2,920,672	:				Restr	icted Fund Bala	nce	\$1	1,673,489
Net Income	\$8,268,739	Total Asset	S		\$121,929,306	Total	Liabilities & Fun	d Balance	\$121	1,929,306
	. , , ,				. , , ,					,

### 182 Aurora St. Luke's South Shore

5900 S Lake Dr Cudahy, WI 53110 414-489-9000 Fiscal Year: Type: 01/01 to 12/31

GMS General Medical & Surgical County: Analysis Area: Milwaukee Milwaukee County (2B)

Volume Group: 5

14-489-9000	Control:	Other Not-For-Profit
	00.1	•

<del></del>			Contro	Ji. O	1101 1401-1 01-1 10	7111				
			All GMS Ho	spitals	Analysis .	Area	Volume G	roup	FY 2023 vs. 2022	
				'	2B		5	•		
Selected Utilization Statistics		FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)		1 1 2020	valuo	ratio	value	rtatio	valuo	ratio	1 1 2022	rtatio
Adult Medical-Surgical		45.9%	61.5%	0.75	76.0%	0.60	54.8%	0.84	44.3%	1.04
Obstetrics		0.0%	41.1%	0.73 N/A	50.2%	N/A	34.5%	N/A	0.0%	N/A
Pediatrics		0.0%	67.0%	N/A	92.5%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital		56.3%	61.6%	0.91	76.0%	0.74	59.6%	0.94	40.3%	1.40
Average Census (Patients)			01.070	0.9.1	70.070			0.94	40.370	
Adult Medical-Surgical		31.7	24.9	1.27	84.6	0.37	15.8	2.00	30.6	1.04
Obstetrics		0.0	5.0	N/A	19.6	N/A	2.9	N/A	0.0	N/A
Pediatrics		0.0	1.7	N/A	9.0	N/A	0.0	N/A	0.0	N/A
Total Hospital		45.6	44.9	1.01	130.7	0.35	29.6	1.54	47.2	0.97
Average Length of Stay (Days)										
Adult Medical-Surgical		4.9	4.5	1.08	5.4	0.90	4.2	1.18	5.2	0.95
Obstetrics		0.0	2.4	N/A	2.6	N/A	2.3	N/A	0.0	N/A
Pediatrics		0.0	3.8	N/A	3.4	N/A	0.0	N/A	0.0	N/A
Total Hospital		4.9	4.9	1.00	6.0	0.81	4.4	1.12	5.2	0.93
Surgical Operations									<del></del>	
Inpatient		408	989	0.41	2,630	0.16	409	1.00	359	1.14
Outpatient		1,898	4,208	0.45	5,126	0.37	2,735	0.69	1,528	1.24
Inpatient as % of All Surgeries		17.7%	19.0%	0.93	33.9%	0.52	13.0%	1.36	19.0%	0.93
Outpatient Visits										
Non-Emergency Visits		33,833	131,799	0.26	218,170	0.16	92,528	0.37	29,026	1.17
Emergency Visits		22,985	16,822	1.37	34,394	0.67	17,976	1.28	22,836	1.01
Full-Time Equivalents (FTEs)										
Administrators		5.0	17.5	0.29	42.7	0.12	12.7	0.39	6.0	0.83
Nurses, Licensed		175.6	232.9	0.75	550.7	0.32	137.2	1.28	173.3	1.01
Ancillary Nursing Personnel		66.3	42.6	1.56	120.2	0.55	29.9	2.22	75.1	0.88
All Other Personnel		341.9	453.0	0.75	947.6	0.36	239.1	1.43	340.9	1.00
Total FTEs		588.8	746.0	0.79	1,661.2	0.35	418.9	1.41	595.2	0.99
FTEs per 100 Patient Census (Ad	iusted)									
Administrators	,	3.5	12.3	0.28	14.4	0.24	10.9	0.32	3.9	0.90
Nurses, Licensed		122.7	163.8	0.75	185.1	0.66	117.7	1.04	111.8	1.10
Ancillary Nursing Personnel		46.3	30.0	1.55	40.4	1.15	25.6	1.81	48.4	0.96
All Other Personnel		238.9	318.6	0.75	318.5	0.75	205.0	1.17	220.0	1.09
Total FTEs		411.4	524.6	0.78	558.3	0.74	359.2	1.15	384.1	1.07
Total Hospital:		Contract with: Medicare-certified Swing Beds: Newborn N		Nursery:						
Beds Set Up & Staffed	81	Health Maintenance			verage Beds Us		0 Bassine			
	413	Organization (HMC	)) Yes		ischarges		0	Total Births		0
•	634	Preferred Provider	•		patient Days		0	Newbo	orn Days	0
•		rielelled riovidel	、 Yes		•				•	

Yes

Organization (PPO)

### 182 Aurora St. Luke's South Shore

Cudahy, WI 53110

•		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care ´	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	69	2,359	11,559	45.9%	31.7	4.9
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	2	0	0	0	0.0%	0.0	0.0
Other Acute	2	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	767	2,702	0.0%	7.4	3.5
Alcoholism/chemical dependency	2	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	1	12	296	2,373	54.2%	6.5	8.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	3_	0	0_	0_	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	5	0	5.0	Surgical Personnel		13	3	14.8
Physicians & Dentists	29	12	30.1	Radiological Services Personnel		26	13	29.9
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		8	3	8.0
Dental Hygienists	0	0	0.0	Occupational Therapists		3	6	5.0
Registered Nurses	139	61	165.6	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		8	5	9.7
Licensed Practical Nurses	3	2	3.0	Physical Therapy Assistants/Aides		0	4	2.1
Ancillary Nursing Personnel	36	77	66.3	Recreational Therapists		0	0	0.0
Physician Assistants	4	1	4.0	Dietitians & Nutritionists		0	2	1.5
Nurse Practitioners	7	0	7.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		6	5	8.3
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		35	15	38.5
Health Info Mgmt-Administrators/Technicians	5	4	8.0	All Other Personnel		95	52	115.4
Pharmacy Personnel	20	8	22.9					
Clinical Laboratory Personnel	21	10	26.1		Total	479	286	588.8

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 182 Aurora St. Luke's South Shore

Cudahy, WI 53110	10.10		All GMS Hos	spitals	Analysis Are	a	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	2B Value	Ratio	5 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	<b>Gross Patient Revenue</b>									
Medicare	\$299,788,897	56.6%	48.2%	1.17	47.5%	1.19	51.3%	1.10	54.6%	1.04
Medical Assistance	\$97,794,627	18.5%	14.2%	1.30	20.6%	0.89	15.3%	1.21	19.4%	0.95
Commercial	\$116,072,857	21.9%	32.4%	0.68	29.1%	0.75	29.5%	0.74	23.4%	0.94
All Other	\$15,842,075	3.0%	5.2%	0.57	2.7%	1.09	3.8%	0.78	2.6%	1.17
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$257,835,849	48.7%	37.1%	1.31	38.0%	1.28	39.7%	1.23	46.0%	1.06
Medical Assistance	\$81,888,304	15.5%	11.2%	1.38	16.0%	0.97	12.1%	1.28	17.0%	0.91
Commercial	\$58,761,350	11.1%	14.9%	0.74	14.2%	0.78	13.1%	0.85	10.7%	1.03
Charity Care	\$5,938,584	1.1%	0.7%	1.54	1.0%	1.18	0.8%	1.37	1.2%	0.96
Bad Debt	\$5,939,169	1.1%	0.8%	1.32	0.8%	1.47	1.2%	0.95	0.9%	1.29
All Other	\$5,006,440	0.9%	3.1%	0.30	1.4%	0.67	2.2%	0.42	1.0%	0.90
Total Deductions	\$415,369,696	78.4%	67.9%	1.16	71.4%	1.10	69.2%	1.13	76.8%	1.02
Other Revenue & Net Gains of										
Other Revenue as % of Total		2.9%	6.4%	0.46	9.2%	0.32	3.8%	0.76	2.2%	1.31
Net Gains/Losses as % of N	Net Income	0.9%	11.1%	0.08	N/A	N/A	15.2%	0.06	0.0%	N/A
Expenses as % of Total Expe	nses									
Salary/Fringe Benefits	\$46,969,947	43.1%	41.6%	1.04	33.3%	1.29	40.1%	1.08	44.0%	0.98
Supplies & Services	\$58,177,265	53.4%	52.7%	1.01	61.4%	0.87	54.4%	0.98	52.4%	1.02
Capital Component	\$3,787,556	3.5%	5.7%	0.61	5.3%	0.66	5.5%	0.63	3.6%	0.97
Fiscal Statistics										
Operating Margin (%)		7.3%	6.4%	1.15	9.2%	0.80	5.0%	1.48	3.1%	2.39
Total Hospital Net Income (	%)	7.4%	7.1%	1.04	5.8%	1.28	5.8%	1.27	3.1%	2.41
Return on Equity (%)	•	3.5%	3.1%	1.13	4.0%	0.86	2.3%	1.49	1.5%	2.35
Current Ratio		23.7	2.9	8.25	13.4	1.76	2.8	8.47	27.5	0.86
Days in Net Patient Accoun	ts Receivable	66.6	85.9	0.77	55.9	1.19	86.5	0.77	65.3	1.02
Average Payment Period		32.4	125.5	0.26	25.4	1.27	128.9	0.25	25.8	1.26
Equity Financing (%)		96.2%	57.8%	1.67	88.1%	1.09	62.5%	1.54	91.7%	1.05
Long-Term Debt to Equity R	Ratio	0.0	0.4	N/A	0.1	N/A	0.3	N/A	0.0	N/A
Times Interest Earned		22.6	12.0	1.88	9.8	2.32	12.9	1.75	6.2	3.65
Total Asset Turnover		0.5	0.4	1.09	0.7	0.65	0.4	1.18	0.5	0.98
Average Age of Plant (Years	s)	18.8	19.6	0.96	13.4	1.40	21.5	0.88	17.4	1.08
Increase (Decrease) Total N	Net Patient Revenue	7.3%	3.9%	1.84	2.3%	3.15	0.2%	38.00	-4.3%	N/A
Outpatient Gross Revenue	(% of Total GPR)	66.4%	67.6%	0.98	56.1%	1.18	74.2%	0.89	65.0%	1.02
Net Revenue Statistics	• • • • • • • • • • • • • • • • • • • •									
Inpatient Net Revenue per I	Discharge	\$11,398	\$19,469	0.59	\$27,430	0.42	\$12,524	0.91	\$8,193	1.39
Inpatient Net Revenue per I	Day	\$2,216	\$3,859	0.57	\$4,579	0.48	\$2,770	0.80	\$1,361	1.63
Outpatient Net Revenue pe	r Visit	\$1,429	\$875	1.63	\$907	1.58	\$766	1.87	\$1,608	0.89
Income Stat	tement	:	As	sets		: '	Liabili	ities & Fun	d Balances	
Gross Patient Revenue (GPR)	\$529,498,457	Cash & Ca	sh Equivalents		\$193,564,711	Curre	nt Liabilities		\$9	,385,126
Less Deductions	\$415,369,696		t Receivables		\$20,821,233	Long-	Term Debt			\$0
Net Patient Revenue	\$114,128,761	Other Rece			\$586,968		Liabilities		;	\$120,955
Plus Other Revenue	\$3,437,874	:			. ,		total			,506,081
Total Revenue	\$117,566,635	Land, Build	lings & Equipmer	nt (Net)	\$29,552,051	:				
Less Expenses	\$108,934,768	Other Asse		` '	\$7,674,593	Unres	stricted Fund Ba	lance	\$242	2,693,476
Non-Operating Gains/Losses	\$78,035				•		icted Fund Bala			\$0
Net Income	\$8,709,902	Total Asset	s		\$252,199,556		Liabilities & Fur		\$252	2,199,557
	, , , , , , , , , , , , , , , , , , , ,				, , , , , , , , ,			_	,	, , ,

#### 024 Cumberland Healthcare

1705 16th Ave Cumberland, WI 54829

Discharges .

Inpatient Days

260

1,123

715-822-2741

Fiscal Year:

Control:

Type: GMS

Critical Access Hospital

Other Not-For-Profit

07/01 to 06/30

County: Barron

Analysis Area: West Central (5A)

Volume Group: 1

		All GMS Hospitals Analysis Area		Volume G	Volume Group		s. 2022		
				5A		1			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	34.2%	61.5%	0.56	56.8%	0.60	13.7%	2.50	20.9%	1.64
Obstetrics	0.0%	41.1%	N/A	34.7%	N/A	0.0%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	95.3%	N/A	0.0%	N/A
Total Hospital	34.2%	61.6%	0.55	54.3%	0.63	19.0%	1.80	20.9%	1.64
Average Census (Patients)	_ ,								
Adult Medical-Surgical	3.1	24.9	0.12	12.6	0.24	1.7	1.82	3.3	0.92
Obstetrics	0.0	5.0	N/A	2.6	N/A	0.0	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.3	N/A	0.0	N/A
Total Hospital	3.1	44.9	0.07	18.5	0.17	2.5	1.25	3.3	0.92
Average Length of Stay (Days)									
Adult Medical-Surgical	4.3	4.5	0.95	4.3	1.00	3.5	1.24	4.0	1.09
Obstetrics	0.0	2.4	N/A	2.3	N/A	0.0	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	0.0	N/A	3.2	N/A	0.0	N/A
Total Hospital	4.3	4.9	0.89	4.4	0.98	4.4	0.98	2.4	1.77
Surgical Operations									
Inpatient	35	989	0.04	358	0.10	63	0.56	18	1.94
Outpatient	281	4,208	0.07	2,715	0.10	1,640	0.17	226	1.24
Inpatient as % of All Surgeries	11.1%	19.0%	0.58	11.6%	0.95	3.7%	3.01	7.4%	1.50
Outpatient Visits									
Non-Emergency Visits	15,112	131,799	0.11	80,185	0.19	15,186	1.00	13,208	1.14
Emergency Visits	3,055	16,822	0.18	8,854	0.35	3,910	0.78	3,061	1.00
Full-Time Equivalents (FTEs)									
Administrators	1.0	17.5	0.06	10.4	0.10	1.9	0.53	1.0	1.00
Nurses, Licensed	40.8	232.9	0.18	132.4	0.31	31.3	1.30	45.0	0.91
Ancillary Nursing Personnel	10.0	42.6	0.23	20.9	0.48	6.3	1.59	15.6	0.64
All Other Personnel	137.2	453.0	0.30	273.9	0.50	60.7	2.26	114.8	1.19
Total FTEs	189.0	746.0	0.25	437.6	0.43	100.2	1.89	176.4	1.07
FTEs per 100 Patient Census (Adjusted)									
Administrators	5.7	12.3	0.46	13.2	0.43	12.8	0.44	2.6	2.20
Nurses, Licensed	231.0	163.8	1.41	167.9	1.38	213.7	1.08	115.9	1.99
Ancillary Nursing Personnel	56.7	30.0	1.89	26.5	2.13	43.1	1.31	40.0	1.41
All Other Personnel	777.3	318.6	2.44	347.5	2.24	414.9	1.87	295.6	2.63
Total FTEs	1,070.6	524.6	2.04	555.1	1.93	684.6	1.56	454.1	2.36
Total Hospital:	Contract with:		Medicare-certified Swing Beds: Newborn Nur						
Beds Set Up & Staffed 9	Health Maintenance	e No	A	verage Beds Us	ed	1	Bassi	nets	0

No

Yes

Discharges

Inpatient Days

33

472

Total Births

Newborn Days

0

0

Organization (HMO)

Organization (PPO)

Preferred Provider

### 024 Cumberland Healthcare

Cumberland, WI 54829

Cumpenand, WI 54629		Beds Set Up & Staffed				Average Census	Average Length of Stay
Innational Compiles Anna	Level of		Discharges &	Patient Days	Occupancy		-
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	2	9	260	1,123	34.2%	3.1	4.3
Orthopedic	5	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	5	0	0	0	0.0%	0.0	0.0
Hospice	4	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	2	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	5	0	0	0	0.0%	0.0	0.0
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	5	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	4	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	F	-ull-Time	Part-Time	FTE
Administrators/Assistant Administrators	1	0	1.0	Surgical Personnel		2	1	3.9
Physicians & Dentists	4	0	4.0	Radiological Services Personnel		7	0	7.0
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		0	2	4.9
Dental Hygienists	0	0	0.0	Occupational Therapists		2	0	2.0
Registered Nurses	29	7	34.7	Occupational Therapy Assistants/Aides		1	0	1.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		6	1	6.5
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		2	0	2.0
Ancillary Nursing Personnel	9	1	10.0	Recreational Therapists		0	0	0.0
Physician Assistants	2	0	2.0	Dietitians & Nutritionists		1	0	1.0
Nurse Practitioners	5	0	5.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	2	1.1	Social Workers		1	0	1.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		24	4	26.6
Health Info Mgmt-Administrators/Technicians	5	0	5.0	All Other Personnel		44	1	44.6
Pharmacy Personnel	5	0	5.0					
Clinical Laboratory Personnel	8	2	9.6		Total	169	21	189.0

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 024 Cumberland Healthcare

024 Cumberland Healthcare				ı	İ		İ			
Cumberland, WI 54829			All GMS Ho	spitals	Analysis Are	ea	Volume Gr	oup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	5A Value	Ratio	1 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$31,352,322	52.8%	48.2%	1.10	51.7%	1.02	44.4%	1.19	52.3%	1.01
Medical Assistance	\$9,527,030	16.1%	14.2%	1.13	12.2%	1.32	14.1%	1.13	12.8%	1.25
Commercial	\$16,076,863	27.1%	32.4%	0.84	31.5%	0.86	37.2%	0.73	27.7%	0.98
All Other	\$2,381,757	4.0%	5.2%	0.77	4.7%	0.86	4.3%	0.94	7.2%	0.56
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$15,514,014	26.1%	37.1%	0.71	34.8%	0.75	25.2%	1.04	23.4%	1.12
Medical Assistance	\$6,139,677	10.3%	11.2%	0.93	8.8%	1.17	10.0%	1.03	8.0%	1.29
Commercial	\$5,420,768	9.1%	14.9%	0.61	10.5%	0.87	12.1%	0.76	8.7%	1.05
Charity Care	\$124,945	0.2%	0.7%	0.29	0.4%	0.56	0.3%	0.63	0.2%	1.39
Bad Debt	\$1,112,429	1.9%	0.8%	2.21	1.1%	1.64	0.8%	2.25	1.6%	1.17
All Other	\$1,190,879	2.0%	3.1%	0.64	3.0%	0.66	3.5%	0.58	3.2%	0.63
Total Deductions	\$29,502,712	49.7%	67.9%	0.73	58.7%	0.85	51.9%	0.96	45.1%	1.10
Other Revenue & Net Gains of										
Other Revenue as % of Tota		1.0%	6.4%	0.16	4.2%	0.24	3.9%	0.26	0.9%	1.06
Net Gains/Losses as % of N	let Income	N/A	11.1%	N/A	33.8%	N/A	5.4%	N/A	136.2%	N/A
Expenses as % of Total Expenses										
Salary/Fringe Benefits	\$17,738,188	52.2%	41.6%	1.26	48.8%	1.07	47.1%	1.11	52.3%	1.00
Supplies & Services	\$12,113,468	35.6%	52.7%	0.68	46.5%	0.77	43.9%	0.81	39.6%	0.90
Capital Component	\$4,133,441	12.2%	5.7%	2.12	4.7%	2.59	9.0%	1.35	8.1%	1.50
Fiscal Statistics										
Operating Margin (%)		-12.8%	6.4%	N/A	4.9%	N/A	7.7%	N/A	-1.5%	8.38
Total Hospital Net Income (9	%)	-9.5%	7.1%	N/A	7.2%	N/A	8.1%	N/A	4.0%	N/A
Return on Equity (%)	,	-4.4%	3.1%	N/A	1.3%	N/A	8.5%	N/A	2.7%	N/A
Current Ratio		1.9	2.9	0.65	1.1	1.65	2.4	0.77	3.5	0.53
Days in Net Patient Account	s Receivable	55.6	85.9	0.65	210.1	0.26	60.0	0.93	64.7	0.86
Average Payment Period		58.8	125.5	0.47	460.7	0.13	45.4	1.29	49.9	1.18
Equity Financing (%)		0.0%	57.8%	N/A	38.6%	N/A	37.9%	N/A	0.0%	N/A
Long-Term Debt to Equity R	atio	0.0	0.4	N/A	0.9	N/A	1.0	N/A	0.0	N/A
Times Interest Earned		-9.0	12.0	N/A	22.9	N/A	7.3	N/A	332.3	N/A
Total Asset Turnover		0.5	0.4	1.06	0.2	2.56	1.0	0.43	0.6	0.71
Average Age of Plant (Years	s)	6.3	19.6	0.32	56.0	0.11	5.6	1.12	8.6	0.73
Increase (Decrease) Total N		-2.5%	3.9%	N/A	7.4%	N/A	7.6%	N/A	26.4%	N/A
Outpatient Gross Revenue (		82.9%	67.6%	1.23	76.6%	1.08	83.4%	0.99	87.8%	0.94
Net Revenue Statistics	(									
Inpatient Net Revenue per D	Discharge	\$21,430	\$19,469	1.10	\$17.024	1.26	\$20,257	1.06	\$6,836	3.13
Inpatient Net Revenue per D		\$3,809	\$3,859	0.99	\$3,633	1.05	\$3,306	1.15	\$1,635	2.33
Outpatient Net Revenue per		\$1,357	\$875	1.55	\$979	1.39	\$992	1.37	\$1,709	0.79
Income Stat				sets	70.0	-	•		d Balances	
Gross Patient Revenue (GPR)	\$59,337,972	Cash & Ca	sh Equivalents		\$258,271	Curre	ent Liabilities			1,910,956
Less Deductions	\$29,502,712		t Receivables		\$4,548,162		-Term Debt			),768,687
Net Patient Revenue	\$29,835,260				\$1,367,786	,	Liabilities			),681,252
Plus Other Revenue	\$304,648	Other Receivables			ψ1,001,100		ototal			6,360,895
Total Revenue	\$30,139,908				\$24,136,474	Jul	101		ΨΟ	,,500,000
Less Expenses	\$33,985,097	Other Asse		(1101)	\$36,050,202	Unres	stricted Fund Ba	lance		\$0
Non-Operating Gains/Losses	\$893,896				φου,σου,202	Restricted Fund Balance			\$0 \$0	
Net Income	-\$2,951,293	Total Asset	s		\$66,360,895		Liabilities & Fun		\$66	6,360,895
HOURIO	-ψ2,301,230	10(0) 7336	.0		Ψυυ,υυυ,υθυ	Total	LIGORIUGO & I UII	a Dalai ioe	φυι	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

025 Memorial Hospital of Lafayette Co.

800 Clay Street Darlington, WI 53530 608-776-4466 Fiscal Year: Type: 01/01 to 12/31 GMS

GMS Analysis Area: Critical Access Hospital Volume Group:

County: Lafayette Analysis Area: Southern (1)

Control: County

		All GMS Hospitals		Analysis Area		Volume Group		FY 2023 vs. 2022			
				1		1					
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio		
Occupancy Rate (%)											
Adult Medical-Surgical	4.5%	61.5%	0.07	59.9%	0.08	13.7%	0.33	7.2%	0.62		
Obstetrics	0.0%	41.1%	N/A	39.5%	N/A	0.0%	N/A	0.0%	N/A		
Pediatrics	0.0%	67.0%	N/A	66.9%	N/A	95.3%	N/A	0.0%	N/A		
Total Hospital	5.4%	61.6%	0.09	61.8%	0.09	19.0%	0.28	7.2%	0.74		
Average Census (Patients)											
Adult Medical-Surgical	1.1	24.9	0.05	26.8	0.04	1.7	0.67	1.8	0.62		
Obstetrics	0.0	5.0	N/A	4.5	N/A	0.0	N/A	0.0	N/A		
Pediatrics	0.0	1.7	N/A	2.8	N/A	0.3	N/A	0.0	N/A		
Total Hospital	1.3	44.9	0.03	55.6	0.02	2.5	0.54	1.8	0.74		
Average Length of Stay (Days)											
Adult Medical-Surgical	2.5	4.5	0.54	4.5	0.55	3.5	0.71	2.5	0.97		
Obstetrics	0.0	2.4	N/A	2.6	N/A	0.0	N/A	0.0	N/A		
Pediatrics	0.0	3.8	N/A	4.6	N/A	3.2	N/A	0.0	N/A		
Total Hospital	2.2	4.9	0.46	5.1	0.44	4.4	0.50	2.5	0.87		
Surgical Operations											
Inpatient	71	989	0.07	948	0.07	63	1.13	75	0.95		
Outpatient	585	4,208	0.14	4,423	0.13	1,640	0.36	450	1.30		
Inpatient as % of All Surgeries	10.8%	19.0%	0.57	17.6%	0.61	3.7%	2.95	14.3%	0.76		
Outpatient Visits											
Non-Emergency Visits	31,379	131,799	0.24	185,542	0.17	15,186	2.07	25,470	1.23		
Emergency Visits	2,128	16,822	0.13	18,373	0.12	3,910	0.54	2,001	1.06		
Full-Time Equivalents (FTEs)											
Administrators	6.0	17.5	0.34	18.2	0.33	1.9	3.19	5.0	1.20		
Nurses, Licensed	48.0	232.9	0.21	281.6	0.17	31.3	1.53	46.4	1.04		
Ancillary Nursing Personnel	12.8	42.6	0.30	39.5	0.32	6.3	2.03	12.3	1.04		
All Other Personnel	85.5	453.0	0.19	649.6	0.13	60.7	1.41	81.7	1.05		
Total FTEs	152.3	746.0	0.20	989.0	0.15	100.2	1.52	145.4	1.05		
FTEs per 100 Patient Census (Adjusted)											
Administrators	53.9	12.3	4.38	11.4	4.72	12.8	4.20	45.0	1.20		
Nurses, Licensed	431.3	163.8	2.63	176.3	2.45	213.7	2.02	417.4	1.03		
Ancillary Nursing Personnel	115.0	30.0	3.84	24.8	4.65	43.1	2.67	110.7	1.04		
All Other Personnel	768.2	318.6	2.41	406.7	1.89	414.9	1.85	735.6	1.04		
Total FTEs	1,368.4	524.6	2.61	619.1	2.21	684.6	2.00	1,308.7	1.05		
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	born Nursery:			

Beds Set Up & Staffed 25
Discharges 221
Inpatient Days 491

ntract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

Yes Yes Medicare-certified Swing Beds: Average Beds Used Discharges Inpatient Days

Newbor 25 Bass 36 Tota 271 New

Bassinets 0
Total Births 0
Newborn Days 0

# **025 Memorial Hospital of Lafayette Co.** Darlington, WI 53530

-		Beds Set Up				Average	Average	
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay	
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)	
General Medical-Surgical								
Adult Medical-Surgical, Acute	2	25	166	411	4.5%	1.1	2.5	
Orthopedic	2	0	55	80	0.0%	0.2	1.5	
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0	
Hospice	4	0	0	0	0.0%	0.0	0.0	
Acute Long-Term Care	2	0	0	0	0.0%	0.0	0.0	
Other Acute	2	0	0	0	0.0%	0.0	0.0	
Pediatric, acute	5	0	0	0	0.0%	0.0	0.0	
Obstetrics	5	0	0	0	0.0%	0.0	0.0	
Psychiatric	5	0	0	0	0.0%	0.0	0.0	
Alcoholism/chemical dependency	5	0		0	0.0%	0.0	0.0	
ICU/CCU								
Medical-Surgical Intensive Care	5	0	0	0	0.0%	0.0	0.0	
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0	
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0	
Burn Care	5	0	0	0	0.0%	0.0	0.0	
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0	
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0	
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0	
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0	
Subacute care	5	0	0	0	0.0%	0.0	0.0	
Other inpatient	5	0	0	0	0.0%	0.0	0.0	

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	6	0	6.0	Surgical Personnel		1	0	1.0
Physicians & Dentists	7	0	7.0	Radiological Services Personnel		6	3	7.5
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		2	0	2.0
Dental Hygienists	0	0	0.0	Occupational Therapists		0	0	0.0
Registered Nurses	39	5	42.0	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		3	1	3.6
Licensed Practical Nurses	2	0	2.0	Physical Therapy Assistants/Aides		1	0	1.0
Ancillary Nursing Personnel	11	4	12.8	Recreational Therapists		0	0	0.0
Physician Assistants	4	1	4.8	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	4	0	4.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	2	1.3
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		0	0	0.0
Health Info Mgmt-Administrators/Technicians	8	0	8.0	All Other Personnel		32	3	33.7
Pharmacy Personnel	2	0	2.0					
Clinical Laboratory Personnel	5	1	5.7		Total	141	20	152.3

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 025 Memorial Hospital of Lafayette Co.

Darlington, WI 53530			All GMS Hospitals		Analysis Area		Volume Group		FY 2023 vs. 2022	
Selected Financial Statistics		FY 2023	Value	Ratio	1 Value	Ratio	1 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total Gross Patient Revenue										
Medicare	\$26,479,059	54.0%	48.2%	1.12	43.0%	1.26	44.4%	1.22	55.0%	0.98
Medical Assistance	\$4,413,177	9.0%	14.2%	0.63	12.2%	0.74	14.1%	0.64	9.0%	1.00
Commercial	\$17,667,672	36.0%	32.4%	1.11	35.7%	1.01	37.2%	0.97	35.1%	1.03
All Other	\$475,386	1.0%	5.2%	0.19	9.2%	0.11	4.3%	0.23	0.9%	1.09
Deductions as % of Total Gros	ss Patient Revenue									
Medicare	\$10,976,016	22.4%	37.1%	0.60	33.3%	0.67	25.2%	0.89	22.7%	0.98
Medical Assistance	\$2,414,524	4.9%	11.2%	0.44	9.7%	0.51	10.0%	0.49	4.9%	1.00
Commercial	\$6,965,963	14.2%	14.9%	0.95	17.9%	0.79	12.1%	1.18	13.0%	1.09
Charity Care	\$91,839	0.2%	0.7%	0.26	0.6%	0.30	0.3%	0.56	0.5%	0.38
Bad Debt	\$535,940	1.1%	0.8%	1.29	0.9%	1.19	0.8%	1.31	0.2%	6.47
All Other	\$147,807	0.3%	3.1%	0.10	5.1%	0.06	3.5%	0.09	0.4%	0.85
Total Deductions	\$21,132,089	43.1%	67.9%	0.63	67.5%	0.64	51.9%	0.83	41.7%	1.03
Other Revenue & Net Gains o										
Other Revenue as % of Tota		8.1%	6.4%	1.26	3.6%	2.23	3.9%	2.05	3.1%	2.62
Net Gains/Losses as % of N		14.4%	11.1%	1.30	53.3%	0.27	5.4%	2.68	8.3%	1.74
Expenses as % of Total Exper										
Salary/Fringe Benefits	\$16,503,661	50.9%	41.6%	1.22	45.0%	1.13	47.1%	1.08	47.1%	1.08
Supplies & Services	\$12,903,053	39.8%	52.7%	0.76	48.7%	0.82	43.9%	0.91	47.8%	0.83
Capital Component	\$3,020,359	9.3%	5.7%	1.62	6.4%	1.46	9.0%	1.04	5.1%	1.81
Fiscal Statistics	Ψο,ο2ο,οσοί					!!!!		! !		! : • ! .
Operating Margin (%)		-6.8%	6.4%	N/A	3.7%	N/A	7.7%	N/A	3.8%	N/A
Total Hospital Net Income (%)		-8.1%	7.1%	N/A	7.7%	N/A	8.1%	N/A	4.2%	N/A
Return on Equity (%)		-6.9%	3.1%	N/A	3.8%	N/A	8.5%	N/A	5.5%	N/A
Current Ratio		1.6	2.9	0.55	3.0	0.52	2.4	0.65	2.5	0.63
Days in Net Patient Accounts Receivable		55.6	85.9	0.65	65.9	0.84	60.0	0.93	48.2	1.15
Average Payment Period		65.2	125.5	0.52	98.2	0.66	45.4	1.44	37.5	1.74
Equity Financing (%)		57.1%	57.8%	0.99	50.5%	1.13	37.9%	1.51	76.4%	0.75
Long-Term Debt to Equity Ra	atio	0.3	0.4	0.64	0.4	0.60	1.0	0.24	0.0	N/A
Times Interest Earned	atio	-2.1	12.0	N/A	9.1	N/A	7.3	N/A	91.2	N/A
Total Asset Turnover		0.9	0.4	2.01	0.5	1.80	1.0	0.82	1.3	0.65
Average Age of Plant (Years	1	6.6	19.6	0.34	15.8	0.42	5.6	1.17	14.1	0.47
Increase (Decrease) Total N		8.5%	3.9%	2.16	7.9%	1.07	7.6%	1.13	6.6%	1.29
Outpatient Gross Revenue (		87.9%	67.6%	1.30	64.7%	1.36	83.4%	1.05	83.7%	1.05
Net Revenue Statistics	70 OF TOTAL OF TY	07.370	07.070	1.30.	04.7.70	1.90	09.470	1.05	09.77	1.00
Inpatient Net Revenue per D	)ischarge	\$15,828	\$19,469	0.81	\$21,761	0.73	\$20,257	0.78	\$17,170	0.92
Inpatient Net Revenue per D		\$4,419	\$3,859	1.15	\$4,214	1.05	\$3,306	1.34	\$4,697	0.94
Outpatient Net Revenue per		\$721	\$875	0.82	\$819	0.88	\$992	0.73	\$744	0.97
		ψ121			ΨΟΙΘ	:				0.91
Income State		C 0 C-	Assets		<b>#000 040</b>	Liabilities & Fund				450.070
Gross Patient Revenue (GPR)	\$49,035,293	Cash & Cash Equivalents			\$832,248	Current Liabilities Long-Term Debt				5,453,078
_ess Deductions	\$21,132,089	Net Patient Receivables			\$4,254,270	, .				5,050,000
Net Patient Revenue	\$27,903,204	Other Receivables			\$277,637		Liabilities			1,636,199
Plus Other Revenue	\$2,447,220			4 (81-4)	\$18,487,673	Sub	total		\$15	5,139,277
Total Revenue	\$30,350,424			ngs & Equipment (Net)		1		1	***	164 070
Less Expenses	\$32,427,073	Other Asse	eis		\$11,439,119	The state of the s			\$20	),151,670
Non-Operating Gains/Losses	-\$348,470				<b>*</b> 05.000.01=	Restricted Fund Balance			4.5	\$0
Net Income	-\$2,425,119	Total Asset	S		\$35,290,947	lotal	Liabilities & Fun	d Balance	\$35	5,290,947

026 Upland Hills Health Inc

800 Compassion Way, PO Box 800

Dodgeville, WI 53533

Inpatient Days

2,898

Preferred Provider

Organization (PPO)

608-930-8000

Fiscal Year: 10/01 to 09/30

Type: GMS

Control:

Critical Access Hospital Other Not-For-Profit County: Iowa

Analysis Area: Southern (1)

Volume Group: 4

		All GMS Ho	ospitals	Analysis /	Area	Volume G	roup	FY 2023	vs. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	35.5%	61.5%	0.58	59.9%	0.59	42.9%	0.83	38.6%	0.92
Obstetrics	30.2%	41.1%	0.74	39.5%	0.04	20.5%	1.47	33.3%	0.91
Pediatrics	0.0%	67.0%	N/A	66.9%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	31.8%	61.6%	0.52	61.8%	0.51	39.2%	0.81	36.9%	0.86
Average Census (Patients)									
Adult Medical-Surgical	6.0	24.9	0.24	26.8	0.23	9.2	0.66	6.6	0.92
Obstetrics	1.5	5.0	0.30	4.5	0.34	1.1	1.36	1.7	0.91
Pediatrics	0.0	1.7	0.03	2.8	0.02	0.0	0.03	0.1	0.84
Total Hospital	7.9	44.9	0.18	55.6	0.14	12.6	0.63	9.2	0.86
Average Length of Stay (Days)									
Adult Medical-Surgical	3.7	4.5	0.81	4.5	0.81	3.7	0.99	4.2	0.88
Obstetrics	2.3	2.4	0.95	2.6	0.90	2.0	1.14	2.3	1.00
Pediatrics	2.0	3.8	0.53	4.6	0.43	2.0	1.00	1.9	1.05
Total Hospital	3.4	4.9	0.71	5.1	0.68	3.8	0.91	3.5	0.99
Surgical Operations									
Inpatient	156	989	0.16	948	0.16	224	0.70	177	0.88
Outpatient	2,849	4,208	0.68	4,423	0.64	2,033	1.40	2,602	1.09
Inpatient as % of All Surgeries	5.2%	19.0%	0.27	17.6%	0.29	9.9%	0.52	6.4%	0.82
Outpatient Visits									
Non-Emergency Visits	78,100	131,799	0.59	185,542	0.42	77,115	1.01	85,474	0.91
Emergency Visits	9,050	16,822	0.54	18,373	0.49	11,550	0.78	8,008	1.13
Full-Time Equivalents (FTEs)				40.0	0.00	40.0			
Administrators	4.0	17.5	0.23	18.2	0.22	10.6	0.38	4.0	1.00
Nurses, Licensed	99.3	232.9	0.43	281.6	0.35	97.4	1.02	86.7	1.15
Ancillary Nursing Personnel	11.1	42.6	0.26	39.5	0.28	15.0	0.74	10.1	1.10
All Other Personnel	270.1	453.0	0.60	649.6	0.42	210.0	1.29	248.8	1.09
Total FTEs	384.5	746.0	0.52	989.0	0.39	333.0	1.15	349.5	1.10
FTEs per 100 Patient Census (Adjusted)	5.0	40.0	0.40	44.4	0.50	45.0	0.40	0.4	0.07
Administrators	5.9	12.3	0.48	11.4	0.52	15.0	0.40	6.1	0.97
Nurses, Licensed	147.6	163.8	0.90	176.3	0.84	138.1	1.07	133.1	1.11
Ancillary Nursing Personnel	16.5	30.0	0.55	24.8	0.67	21.2	0.78	15.5	1.07
All Other Personnel	401.6	318.6	1.26	406.7	0.99	297.9	1.35	382.0	1.05
Total FTEs	571.7	524.6	1.09	619.1	0.92	472.2	1.21	536.7	1.07
Total Hospital:	Contract with:			care-certified Sv				Nursery:	4
Beds Set Up & Staffed 25	Health Maintenance	Yes		verage Beds Use	ea	1	Bassi		1
Discharges 846	Organization (HMO)	) .55	ט	ischarges		36	Total	BILLUS	234

Yes

Inpatient Days

323

Newborn Days

441

# **026 Upland Hills Health Inc** Dodgeville, WI 53533

<b>3</b> ,		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	09/30/2023	Transfers**	of Care ´	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	17	598	2,205	35.5%	6.0	3.7
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	2	0	11	31	0.0%	0.1	2.8
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	8	16	0.0%	0.0	2.0
Obstetrics	1	5	239	552	30.2%	1.5	2.3
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	1	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	2	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	3	47	94	8.6%	0.3	2.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	4	0	4.0	Surgical Personnel		2	0	2.0
Physicians & Dentists	14	5	18.0	Radiological Services Personnel		3	7	7.0
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		5	3	6.5
Dental Hygienists	0	0	0.0	Occupational Therapists		4	0	4.0
Registered Nurses	36	66	76.4	Occupational Therapy Assistants/Aides		0	3	1.9
Certified Nurse Midwives	0	0	0.0	Physical Therapists		9	4	11.9
Licensed Practical Nurses	8	6	12.2	Physical Therapy Assistants/Aides		3	2	4.1
Ancillary Nursing Personnel	5	12	11.1	Recreational Therapists		0	0	0.0
Physician Assistants	2	0	2.0	Dietitians & Nutritionists		0	2	0.4
Nurse Practitioners	6	1	6.8	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	4	0	4.0	Social Workers		1	1	1.6
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		9	9	14.6
Health Info Mgmt-Administrators/Technicians	11	3	12.6	All Other Personnel		97	76	142.6
Pharmacy Personnel	3	6	6.8					
Clinical Laboratory Personnel	14	6	17.4		Total	248	225	384.5

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 026 Upland Hills Health Inc

026 Upland Hills Health Inc				1	Ī		Ī	,	-	
Dodgeville, WI 53533			All GMS Ho	spitals	Analysis Are	ea	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	1 Value	Ratio	4 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total										
Medicare	\$67,607,976	32.6%	48.2%	0.68	43.0%	0.76	47.9%	0.68	33.1%	0.99
Medical Assistance	\$23,569,895	11.4%	14.2%	0.80	12.2%	0.93	13.8%	0.82	11.2%	1.02
Commercial	\$110,967,692	53.5%	32.4%	1.65	35.7%	1.50	33.5%	1.60	53.3%	1.00
All Other	\$5,278,085	2.5%	5.2%	0.49	9.2%	0.28	4.8%	0.53	2.5%	1.03
<b>Deductions as % of Total Gro</b>	ss Patient Revenue									
Medicare	\$53,449,089	25.8%	37.1%	0.69	33.3%	0.77	33.7%	0.77	27.2%	0.95
Medical Assistance	\$19,181,389	9.2%	11.2%	0.83	9.7%	0.95	10.5%	0.88	8.8%	1.05
Commercial	\$46,948,130	22.6%	14.9%	1.52	17.9%	1.27	14.1%	1.61	19.9%	1.14
Charity Care	\$1,474,436	0.7%	0.7%	0.97	0.6%	1.15	0.6%	1.16	0.8%	0.93
Bad Debt	\$1,043,464	0.5%	0.8%	0.59	0.9%	0.55	1.0%	0.49	0.8%	0.62
All Other	\$3,912,336	1.9%	3.1%	0.60	5.1%	0.37	2.9%	0.64	1.5%	1.27
Total Deductions	\$126,008,844	60.7%	67.9%	0.89	67.5%	0.90	62.8%	0.97	58.9%	1.03
Other Revenue & Net Gains of										
Other Revenue as % of Total		2.9%	6.4%	0.45	3.6%	0.79	6.2%	0.46	2.3%	1.22
Net Gains/Losses as % of N		34.1%	11.1%	3.08	53.3%	0.64	28.7%	1.19	N/A	N/A
Expenses as % of Total Expe										
Salary/Fringe Benefits	\$41,169,784	56.0%	41.6%	1.35	45.0%	1.24	47.2%	1.19	54.5%	1.03
Supplies & Services	\$25,336,800	34.4%	52.7%	0.65	48.7%	0.71	46.1%	0.75	35.4%	0.97
Capital Component	\$7,059,940	9.6%	5.7%	1.67	6.4%	1.51	6.7%	1.44	10.1%	0.95
Fiscal Statistics	Ψ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,					! !	9.1 ./9			
Operating Margin (%)		12.2%	6.4%	1.92	3.7%	3.27	6.7%	1.83	14.5%	0.84
Total Hospital Net Income (9	%)	17.4%	7.1%	2.46	7.7%	2.28	9.1%	1.92	12.6%	1.39
Return on Equity (%)	,,,,	10.2%	3.1%	3.33	3.8%	2.67	4.6%	2.21	7.0%	1.46
Current Ratio		2.2	2.9	0.76	3.0	0.72	14.3	0.15	3.4	0.64
Days in Net Patient Account	s Receivable	36.8	85.9	0.73	65.9	0.56	49.3	0.75	35.6	1.03
Average Payment Period	3 Receivable	42.2	125.5	0.44	98.2	0.43	35.0	1.20	58.4	0.72
Equity Financing (%)		80.0%	57.8%	1.38	50.5%	1.58	57.4%	1.39	75.4%	1.06
Long-Term Debt to Equity R	atio	0.2	0.4	0.59	0.4	0.55	0.1	1.81	0.3	0.82
Times Interest Earned	allo	19.0	12.0	1.58	9.1	2.10	16.7	1.14	12.1	1.57
Total Asset Turnover		0.5	0.4	1.28	0.5	1.15	0.5	1.14	0.6	0.97
	. \	10.9	19.6	0.56	15.8	0.69	11.3	0.97	10.3	1.06
Average Age of Plant (Years		3.5%	3.9%	0.89	7.9%	0.09	3.0%	1.17	13.4%	0.26
Increase (Decrease) Total N										
Outpatient Gross Revenue ( Net Revenue Statistics	% of Iolai GPR)	88.3%	67.6%	1.31	64.7%	1.36	82.2%	1.07	85.4%	1.03
	Nigoborgo	¢47 coo	¢10.460	0.01	<b>004 764</b>	0.01	¢42.006	1 16	¢11 111	1 22
Inpatient Net Revenue per D		\$17,692	\$19,469	0.91	\$21,761	0.81	\$12,086	1.46	\$14,411	1.23
Inpatient Net Revenue per D	•	\$4,875	\$3,859	1.26	\$4,214	1.16	\$3,093	1.58	\$3,944	1.24
Outpatient Net Revenue per		\$767	\$875	0.88	\$819	0.94	\$740	1.04	\$703	1.09
Income Stat				ssets				ities & Fun	d Balances	
Gross Patient Revenue (GPR)	\$207,423,648		sh Equivalents		\$4,377,831		nt Liabilities			7,849,028
Less Deductions	\$126,008,844		t Receivables		\$8,204,905		Term Debt		\$28	3,277,143
Net Patient Revenue	\$81,414,804	Other Rece	eivables		\$718,224		Liabilities			\$0
Plus Other Revenue	\$2,396,187					Sub	ototal		\$36	5,126,171
Total Revenue	\$83,810,991		dings & Equipmer	nt (Net)	\$51,044,014					
Less Expenses	\$73,566,524	Other Asse	ets		\$88,388,453		stricted Fund Ba		\$122	2,197,639
Non-Operating Gains/Losses	\$5,297,489						icted Fund Bala			\$0
Net Income	\$15,541,956	Total Asset	s		\$152,733,427	Total	Liabilities & Fur	nd Balance	\$158	3,323,810

027 AdventHealth Durand

1220 Third Avenue, PO Box 224

Durand, WI 54736 715-672-4211 Fiscal Year: Type: 01/01 to 12/31 GMS County: Analysis Area: Volume Group: Pepin West Central (5A)

Critical Access Hospital

Control: Religious Organization

			All GMS H	ospitals	Analysis <i>i</i> 5A	Area	Volume G 1	roup	FY 2023 vs	3. 2022
Selected Utilization Statistics		FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)										
Adult Medical-Surgical		3.3%	61.5%	0.05	56.8%	0.06	13.7%	0.24	3.8%	0.86
Obstetrics		0.0%	41.1%	N/A	34.7%	N/A	0.0%	N/A	0.0%	N/A
Pediatrics		0.0%	67.0%	N/A	0.0%	N/A	95.3%	N/A	0.0%	N/A
Total Hospital		3.3%	61.6%	0.05	54.3%	0.06	19.0%	0.17	3.8%	0.86
Average Census (Patients)										
Adult Medical-Surgical		0.8	24.9	0.03	12.6	0.06	1.7	0.48	0.9	0.86
Obstetrics		0.0	5.0	N/A	2.6	N/A	0.0	N/A	0.0	N/A
Pediatrics		0.0	1.7	N/A	0.0	N/A	0.3	N/A	0.0	N/A
Total Hospital		0.8	44.9	0.02	18.5	0.04	2.5	0.33	0.9	0.86
Average Length of Stay (Days)										
Adult Medical-Surgical		2.5	4.5	0.55	4.3	0.58	3.5	0.72	2.6	0.96
Obstetrics		0.0	2.4	N/A	2.3	N/A	0.0	N/A	0.0	N/A
Pediatrics		0.0	3.8	N/A	0.0	N/A	3.2	N/A	0.0	N/A
Total Hospital		2.5	4.9	0.52	4.4	0.57	4.4	0.57	2.7	0.95
Surgical Operations										
Inpatient		0	989	N/A	358	N/A	63	N/A	0	N/A
Outpatient		453	4,208	0.11	2,715	0.17	1,640	0.28	197	2.30
Inpatient as % of All Surgeries		0.0%	19.0%	N/A	11.6%	N/A	3.7%	N/A	0.0%	N/A
Outpatient Visits										
Non-Emergency Visits		18,850	131,799	0.14	80,185	0.24	15,186	1.24	28,699	0.66
Emergency Visits		1,668	16,822	0.10	8,854	0.19	3,910	0.43	1,665	1.00
Full-Time Equivalents (FTEs)										
Administrators		1.0	17.5	0.06	10.4	0.10	1.9	0.53	1.0	1.00
Nurses, Licensed		18.8	232.9	0.08	132.4	0.14	31.3	0.60	20.6	0.91
Ancillary Nursing Personnel		7.8	42.6	0.18	20.9	0.37	6.3	1.24	9.9	0.79
All Other Personnel		46.6	453.0	0.10	273.9	0.17	60.7	0.77	45.2	1.03
Total FTEs		74.2	746.0	0.10	437.6	0.17	100.2	0.74	76.6	0.97
FTEs per 100 Patient Census (Adj	justed)									
Administrators		7.9	12.3	0.64	13.2	0.60	12.8	0.61	11.4	0.69
Nurses, Licensed		148.0	163.8	0.90	167.9	0.88	213.7	0.69	235.0	0.63
Ancillary Nursing Personnel		61.5	30.0	2.05	26.5	2.32	43.1	1.43	113.1	0.54
All Other Personnel		367.2	318.6	1.15	347.5	1.06	414.9	0.89	515.8	0.71
Total FTEs		584.6	524.6	1.11	555.1	1.05	684.6	0.85	875.3	0.67
Total Hospital:		Contract with:			care-certified Sv		Newborn		Nursery:	
Beds Set Up & Staffed	25	Health Maintenance	V		verage Beds Use	ed	1	Bassir		0
	118	Organization (HM	O) Yes	D	ischarges		22	Total E	Births	0
Inpatient Days	298	Preferred Provider		Ir	patient Days		166	Newbo	orn Days	0
		1 Tolollog 1 Toyldol	yes							

Yes

Organization (PPO)

# 027 AdventHealth Durand

Durand, WI 54736

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	25	119	298	3.3%	8.0	2.5
Orthopedic	5	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	5	0	0	0	0.0%	0.0	0.0
Hospice	5	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	5	0	0	0	0.0%	0.0	0.0
Obstetrics	5	0	0	0	0.0%	0.0	0.0
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	5	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		ı	Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	F	ull-Time	Part-Time	FTE
Administrators/Assistant Administrators	1	0	1.0	Surgical Personnel		0	1	0.6
Physicians & Dentists	3	1	3.6	Radiological Services Personnel		2	3	4.1
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		1	1	1.1
Dental Hygienists	0	0	0.0	Occupational Therapists		0	0	0.0
Registered Nurses	9	3	10.2	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		0	0	0.0
Licensed Practical Nurses	2	1	2.6	Physical Therapy Assistants/Aides		0	0	0.0
Ancillary Nursing Personnel	4	8	7.8	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	2	0	2.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	1	0	1.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	3	0	3.0	All Other Health Professionals		4	0	4.0
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		18	10	23.7
Pharmacy Personnel	1	1	1.4					
Clinical Laboratory Personnel	5	2	6.2		Total	58	31	74.2

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 027 AdventHealth Durand

Durand, WI 54736			All GMS Ho	spitals	Analysis Are	еа	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	5A Value	Ratio	1 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total (	Gross Patient Revenue									
Medicare	\$20,202,917	61.9%	48.2%	1.29	51.7%	1.20	44.4%	1.40	66.3%	0.93
Medical Assistance	\$2,782,793	8.5%	14.2%	0.60	12.2%	0.70	14.1%	0.60	9.4%	0.90
Commercial	\$9,031,374	27.7%	32.4%	0.86	31.5%	0.88	37.2%	0.74	23.1%	1.20
All Other	\$597,566	1.8%	5.2%	0.35	4.7%	0.39	4.3%	0.43	1.2%	1.52
Deductions as % of Total Gros	s Patient Revenue									
Medicare	\$10,762,795	33.0%	37.1%	0.89	34.8%	0.95	25.2%	1.31	27.8%	1.19
Medical Assistance	\$1,265,423	3.9%	11.2%	0.35	8.8%	0.44	10.0%	0.39	6.4%	0.61
Commercial	\$2,483,730	7.6%	14.9%	0.51	10.5%	0.73	12.1%	0.63	4.5%	1.70
Charity Care	\$340,216	1.0%	0.7%	1.43	0.4%	2.77	0.3%	3.12	0.6%	1.70
Bad Debt	\$513,820	1.6%	0.8%	1.86	1.1%	1.38	0.8%	1.89	1.8%	0.88
All Other	\$102,167	0.3%	3.1%	0.10	3.0%	0.10	3.5%	0.09	0.9%	0.36
Total Deductions	\$15,468,151	47.4%	67.9%	0.70	58.7%	0.81	51.9%	0.91	42.0%	1.13
Other Revenue & Net Gains or										
Other Revenue as % of Total		6.9%	6.4%	1.08	4.2%	1.65	3.9%	1.76	7.7%	0.89
Net Gains/Losses as % of Ne	et Income	N/A	11.1%	N/A	33.8%	N/A	5.4%	N/A	386.0%	N/A
Expenses as % of Total Expen										
Salary/Fringe Benefits	\$8,958,911	56.2%	41.6%	1.35	48.8%	1.15	47.1%	1.19	59.5%	0.94
Supplies & Services	\$6,522,689	40.9%	52.7%	0.78	46.5%	0.88	43.9%	0.93	37.8%	1.08
Capital Component	\$468,437	2.9%	5.7%	0.51	4.7%	0.63	9.0%	0.33	2.7%	1.10
Fiscal Statistics		<del></del>								
Operating Margin (%)		13.4%	6.4%	2.11	4.9%	2.75	7.7%	1.73	7.3%	1.84
Total Hospital Net Income (%	5)	12.8%	7.1%	1.81	7.2%	1.79	8.1%	1.58	-2.8%	N/A
Return on Equity (%)	- /	17.0%	3.1%	5.57	1.3%	13.06	8.5%	2.00	-4.5%	N/A
Current Ratio		2.0	2.9	0.71	1.1	1.82	2.4	0.85	2.5	0.82
Days in Net Patient Accounts	s Receivable	56.9	85.9	0.66	210.1	0.27	60.0	0.95	39.2	1.45
Average Payment Period		124.6	125.5	0.99	460.7	0.27	45.4	2.74	76.6	1.63
Equity Financing (%)		39.8%	57.8%	0.69	38.6%	1.03	37.9%	1.05	34.7%	1.15
Long-Term Debt to Equity Ra	atio	0.5	0.4	1.37	0.9	0.58	1.0	0.52	0.9	0.61
Times Interest Earned		160.1	12.0	13.30	22.9	6.98	7.3	21.82	-33.9	N/A
Total Asset Turnover		1.3	0.4	3.12	0.2	7.53	1.0	1.28	1.8	0.76
Average Age of Plant (Years)	)	2.8	19.6	0.14	56.0	0.05	5.6	0.49	2.5	1.13
Increase (Decrease) Total Ne		9.6%	3.9%	2.43	7.4%	1.30	7.6%	1.27	-5.0%	N/A
Outpatient Gross Revenue (9		93.6%	67.6%	1.38	76.6%	1.22	83.4%	1.12	89.2%	1.05
Net Revenue Statistics										
Inpatient Net Revenue per D	ischarge	\$19,082	\$19,469	0.98	\$17,024	1.12	\$20,257	0.94	\$22,217	0.86
Inpatient Net Revenue per D		\$5,716	\$3,859	1.48	\$3,633	1.57	\$3,306	1.73	\$6,389	0.89
Outpatient Net Revenue per		\$731	\$875	0.84	\$979	0.75	\$992	0.74	\$419	1.75
Income State	ment	1	Δς	sets	*	1	l iahili	ities & Fun	d Balances	
Gross Patient Revenue (GPR)	\$32,614,650	Cash & Ca	sh Equivalents	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	\$7,552,027	Curre	nt Liabilities	ilioo a i aii		5,315,471
Less Deductions	\$15,468,151		t Receivables		\$2,672,788		Term Debt			2,935,431
Net Patient Revenue	\$17,146,499	Other Rece			\$232,264		Liabilities		Ψ2	\$59,853
Plus Other Revenue	\$1,273,732		5.145100		Ψ202,204		total		\$2	3,310,755
Total Revenue	\$18,420,231	Land Build	lings & Equipmer	nt (Net)	\$2,388,297	Cub			Ψ	.,510,100
Less Expenses	\$15,950,037	Other Asse		(. 101)	\$955,468	Unres	stricted Fund Ba	alance	\$5	5,490,089
Non-Operating Gains/Losses	-\$118,457	0 11/01 / 1000	·- <del>-</del>		ψοσο, 100		icted Fund Bala		Ψ	\$0,450,005 \$0
Net Income	\$2,351,737	Total Asset	S		\$13,800,844		Liabilities & Fur		\$13	3,800,844
NOT INCOME	Ψ2,331,737	TOTAL MOSE			ψ10,000,044	iolaii	LIGDIIIIIGS & I'UI	id Dalalice	φι	,,000,0 <del>44</del>

# 028 Aspirus Eagle River Hospital

201 E Hospital Road Eagle River, WI 54521 715-479-7411

Fiscal Year: Type:

07/01 to 06/30 GMS

Critical Access Hospital

Other Not-For-Profit

County: Analysis Area: Vilas

North Central (6)

Volume Group:

Control:

713-479-7411		Contr	oi. C	ulei Not-For-Fit	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		-		
		All GMS Ho	spitals	Analysis	Area	Volume G	roup	FY 2023 vs. 2022	
			*	6		1	•		
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	40.3%	61.5%	0.66	56.9%	0.71	13.7%	2.95	13.7%	2.95
Obstetrics	0.0%	41.1%	N/A	33.7%	N/A	0.0%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	64.1%	N/A	95.3%	N/A	0.0%	N/A
Total Hospital	40.3%	61.6%	0.65	51.1%	0.79	19.0%	2.12	13.7%	2.95
Average Census (Patients)									
Adult Medical-Surgical	4.4	24.9	0.18	14.9	0.30	1.7	2.63	3.7	1.20
Obstetrics	0.0	5.0	N/A	3.0	N/A	0.0	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	2.6	N/A	0.3	N/A	0.0	N/A
Total Hospital	4.4	44.9	0.10	28.6	0.15	2.5	1.79	3.7	1.20
Average Length of Stay (Days)									
Adult Medical-Surgical	5.1	4.5	1.11	4.7	1.09	3.5	1.46	4.7	1.09
Obstetrics	0.0	2.4	N/A	2.4	N/A	0.0	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	4.1	N/A	3.2	N/A	0.0	N/A
Total Hospital	5.1	4.9	1.04	4.1	1.22	4.4	1.14	4.7	1.09
Surgical Operations									
Inpatient	0	989	N/A	1,050	N/A	63	N/A	0	N/A
Outpatient	0	4,208	N/A	4,075	N/A	1,640	N/A	0	N/A
Inpatient as % of All Surgeries	0.0%	19.0%	N/A	20.5%	N/A	3.7%	N/A	0.0%	N/A
Outpatient Visits									
Non-Emergency Visits	15,900	131,799	0.12	89,194	0.18	15,186	1.05	14,280	1.11
Emergency Visits	6,229	16,822	0.37	12,167	0.51	3,910	1.59	5,376	1.16
Full-Time Equivalents (FTEs)									
Administrators	5.8	17.5	0.33	21.2	0.27	1.9	3.08	4.0	1.45
Nurses, Licensed	21.8	232.9	0.09	219.5	0.10	31.3	0.70	22.9	0.95
Ancillary Nursing Personnel	5.5	42.6	0.13	62.9	0.09	6.3	0.87	7.8	0.71
All Other Personnel	30.5	453.0	0.07	424.5	0.07	60.7	0.50	27.1	1.13
Total FTEs	63.5	746.0	0.09	728.1	0.09	100.2	0.63	61.7	1.03
FTEs per 100 Patient Census (Adjuste	ed)								
Administrators	27.6	12.3	2.25	16.3	1.70	12.8	2.15	19.4	1.43
Nurses, Licensed	104.0	163.8	0.63	168.3	0.62	213.7	0.49	110.8	0.94
Ancillary Nursing Personnel	26.3	30.0	0.88	48.2	0.55	43.1	0.61	37.7	0.70
All Other Personnel	145.8	318.6	0.46	325.5	0.45	414.9	0.35	131.1	1.11
Total FTEs	303.7	524.6	0.58	558.3	0.54	684.6	0.44	299.0	1.02
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	Nursery:	
Beds Set Up & Staffed 11	Health Maintenance	V	Avera		Average Beds Used		2 Bassine		0
Discharges 320	Organization (HMC	O) Yes	D	ischarges		62	Total I	Births	0
In a stirut Davis	- '	•	1			700	N.L In	D	•

Discharges 320 Inpatient Days 1,619

Organization (HMO) Preferred Provider Organization (PPO)

Discharges Inpatient Days Yes

62 Total Births 780 Newborn Days

0

# **028 Aspirus Eagle River Hospital** Eagle River, WI 54521

	Level of	Beds Set Up & Staffed	Discharges &	Patient Days	Occupancy	Average Census	Average Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical					, ,	,	` ,
Adult Medical-Surgical, Acute	1	11	320	1,619	40.3%	4.4	5.1
Orthopedic	3	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	3	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0
Burn Care	4	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	2	12	5.8	Surgical Personnel		0	0	0.0
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		5	5	5.6
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		0	0	0.0
Dental Hygienists	0	0	0.0	Occupational Therapists		1	2	1.7
Registered Nurses	12	16	21.8	Occupational Therapy Assistants/Aides		0	1	0.7
Certified Nurse Midwives	0	0	0.0	Physical Therapists		2	5	5.5
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		0	1	0.1
Ancillary Nursing Personnel	5	1	5.5	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		2	0	2.0
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		1	0	1.0
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		6	11	8.7
Pharmacy Personnel	0	1	0.7					
Clinical Laboratory Personnel	4	1	4.1		Total	40	58	63.5

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

### 028 Aspirus Eagle River Hospital

Eagle River, WI 54521	•		All GMS Ho	spitals	Analysis Ar	ea	Volume Gr	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	6 Value	Ratio	1 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$27,116,267	58.7%	48.2%	1.22	51.9%	1.13	44.4%	1.32	58.3%	1.01
Medical Assistance	\$6,183,157	13.4%	14.2%	0.94	13.6%	0.99	14.1%	0.95	13.0%	1.03
Commercial	\$9,833,054	21.3%	32.4%	0.66	28.8%	0.74	37.2%	0.57	22.7%	0.94
All Other	\$3,044,858	6.6%	5.2%	1.26	5.7%	1.15	4.3%	1.54	6.0%	1.09
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$18,614,753	40.3%	37.1%	1.09	38.3%	1.05	25.2%	1.60	35.6%	1.13
Medical Assistance	\$5,042,476	10.9%	11.2%	0.98	10.8%	1.01	10.0%	1.09	9.6%	1.14
Commercial	\$2,478,084	5.4%	14.9%	0.36	10.2%	0.53	12.1%	0.45	6.5%	0.82
Charity Care	\$265,409	0.6%	0.7%	0.79	0.5%	1.19	0.3%	1.72	1.4%	0.41
Bad Debt	\$113,153	0.2%	0.8%	0.29	0.7%	0.37	0.8%	0.29	1.3%	0.19
All Other	\$2,349,474	5.1%	3.1%	1.62	3.7%	1.37	3.5%	1.47	4.1%	1.25
Total Deductions	\$28,863,347	62.5%	67.9%	0.92	64.1%	0.98	51.9%	1.21	58.5%	1.07
Other Revenue & Net Gains of	•									
Other Revenue as % of Tota		1.1%	6.4%	0.18	3.3%	0.34	3.9%	0.29	2.6%	0.43
Net Gains/Losses as % of N	let Income	0.0%	11.1%	N/A	43.0%	N/A	5.4%	N/A	0.1%	N/A
Expenses as % of Total Expe	nses									
Salary/Fringe Benefits	\$9,075,179	55.4%	41.6%	1.33	38.8%	1.43	47.1%	1.18	52.3%	1.06
Supplies & Services	\$6,162,964	37.6%	52.7%	0.71	56.2%	0.67	43.9%	0.86	42.0%	0.90
Capital Component	\$1,138,700	7.0%	5.7%	1.21	4.9%	1.41	9.0%	0.77	5.7%	1.21
Fiscal Statistics	•									
Operating Margin (%)		6.5%	6.4%	1.02	1.4%	4.54	7.7%	0.84	12.0%	0.54
Total Hospital Net Income (	%)	6.5%	7.1%	0.91	2.5%	2.61	8.1%	0.80	12.0%	0.54
Return on Equity (%)		13.8%	3.1%	4.52	0.6%	24.91	8.5%	1.62	25.1%	0.55
Current Ratio		2.1	2.9	0.73	1.0	2.02	2.4	0.87	5.2	0.40
Days in Net Patient Account	ts Receivable	55.0	85.9	0.64	174.2	0.32	60.0	0.92	53.3	1.03
Average Payment Period		31.1	125.5	0.25	378.0	0.08	45.4	0.69	13.4	2.32
Equity Financing (%)		8.8%	57.8%	0.15	34.7%	0.25	37.9%	0.23	21.4%	0.41
Long-Term Debt to Equity R	atio	8.5	0.4	21.72	1.1	7.48	1.0	8.26	3.3	2.55
Times Interest Earned		7.1	12.0	0.59	5.7	1.25	7.3	0.97	15.3	0.47
Total Asset Turnover		2.1	0.4	4.99	0.2	9.64	1.0	2.04	2.1	1.02
Average Age of Plant (Years	s)	1.4	19.6	0.07	39.8	0.04	5.6	0.25	0.9	1.49
Increase (Decrease) Total N	let Patient Revenue	10.5%	3.9%	2.67	3.0%	3.48	7.6%	1.39	5.2%	2.02
Outpatient Gross Revenue	(% of Total GPR)	78.8%	67.6%	1.17	73.4%	1.07	83.4%	0.94	82.1%	0.96
Net Revenue Statistics										
Inpatient Net Revenue per [	Discharge	\$7,944	\$19,469	0.41	\$16,243	0.49	\$20,257	0.39	\$8,710	0.91
Inpatient Net Revenue per I	Day	\$1,265	\$3,859	0.33	\$3,215	0.39	\$3,306	0.38	\$1,395	0.91
Outpatient Net Revenue per	r Visit	\$650	\$875	0.74	\$1,234	0.53	\$992	0.65	\$768	0.85
Income Stat	ement		As	sets		:	Liabili	ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$46,177,335	Cash & Ca	sh Equivalents		\$975	Curre	nt Liabilities		\$1	1,319,301
Less Deductions	\$28,863,347		Receivables		\$2,610,907	Long-	Term Debt			5,129,129
Net Patient Revenue	\$17,313,988	Other Rece			\$0		Liabilities			\$50,000
Plus Other Revenue	\$198,239				, -		total		\$7	7,498,430
Total Revenue	\$17,512,226	Land, Build	lings & Equipmer	nt (Net)	\$5,435,784					
Less Expenses	\$16,376,843	Other Asse		. ,	\$171,446		stricted Fund Ba	lance		\$720,684
Non-Operating Gains/Losses	\$0				•		icted Fund Balaı			\$0
Net Income	\$1,135,384	Total Asset	s		\$8,219,112	Total	Liabilities & Fun	d Balance	\$8	3,219,114
	, , , , , , , , , , , , , , , , , , , ,				. , .,			_	•	. ,

#### 322 Marshfield Medical Center - Eau Claire

2310 Craig Rd

Eau Claire, WI 54701

Fiscal Year: Type: 01/01 to 12/31

County: Analysis Area: Eau Claire West Central (5A)

GMS General Medical & Surgical

Control: Other Not-For-Profit

Volume Group: 6

			All GMS Ho	spitals	Analysis	Area	Volume G	Group	FY 2023	vs. 2022
				-	5A		6	·		
Selected Utilization Statistics		FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)										
Adult Medical-Surgical		59.9%	61.5%	0.97	56.8%	1.05	62.5%	0.96	72.1%	0.83
Obstetrics		34.1%	41.1%	0.83	34.7%	0.08	35.5%	0.96	33.7%	1.01
Pediatrics		0.0%	67.0%	N/A	0.0%	N/A	90.3%	N/A	0.0%	N/A
Total Hospital		57.2%	61.6%	0.93	54.3%	1.05	61.3%	0.93	66.8%	0.86
Average Census (Patients)										
Adult Medical-Surgical		24.5	24.9	0.98	12.6	1.95	27.9	0.88	29.6	0.83
Obstetrics		2.7	5.0	0.54	2.6	1.05	4.2	0.65	2.7	1.01
Pediatrics		0.0	1.7	N/A	0.0	N/A	3.6	N/A	0.0	N/A
Total Hospital		32.1	44.9	0.71	18.5	1.73	54.3	0.59	37.4	0.86
Average Length of Stay (Day	ys)									
Adult Medical-Surgical		5.7	4.5	1.25	4.3	1.32	4.4	1.29	6.0	0.95
Obstetrics		2.2	2.4	0.90	2.3	0.95	2.4	0.90	2.2	1.00
Pediatrics		0.0	3.8	N/A	0.0	N/A	3.4	N/A	0.0	N/A
Total Hospital		5.1	4.9	1.04	4.4	1.15	4.7	1.07	5.4	0.94
Surgical Operations										
Inpatient		825	989	0.83	358	2.31	1,120	0.74	881	0.94
Outpatient		9,144	4,208	2.17	2,715	3.37	5,321	1.72	8,100	1.13
Inpatient as % of All Surge	eries	8.3%	19.0%	0.43	11.6%	0.71	17.4%	0.48	9.8%	0.84
Outpatient Visits										
Non-Emergency Visits		191,306	131,799	1.45	80,185	2.39	201,183	0.95	190,919	1.00
Emergency Visits		10,903	16,822	0.65	8,854	1.23	23,507	0.46	10,860	1.00
Full-Time Equivalents (FTEs	s)					0.50				
Administrators		6.0	17.5	0.34	10.4	0.58	18.1	0.33	3.0	2.00
Nurses, Licensed		291.5	232.9	1.25	132.4	2.20	312.2	0.93	333.9	0.87
Ancillary Nursing Personne	el	25.6	42.6	0.60	20.9	1.23	44.9	0.57	38.4	0.67
All Other Personnel		613.0	453.0	1.35	273.9	2.24	592.5	1.03	685.1	0.89
Total FTEs		936.1	746.0	1.25	437.6	2.14	967.7	0.97	1,060.4	0.88
FTEs per 100 Patient Censu	s (Adjusted)	0.5	40.0	0.00	40.0	0.40	0.7	0.00	4.0	4.00
Administrators		2.5	12.3	0.20	13.2	0.19	9.7	0.26	1.3	1.98
Nurses, Licensed		122.1	163.8	0.75	167.9	0.73	167.7	0.73	141.5	0.86
Ancillary Nursing Personne	el	10.7	30.0	0.36	26.5	0.40	24.1	0.45	16.3	0.66
All Other Personnel		256.7	318.6	0.81	347.5	0.74	318.3	0.81	290.4	0.88
Total FTEs		392.0	524.6	0.75	555.1	0.71	519.9	0.75	449.4	0.87
Total Hospital:		Contract with:			care-certified S				Nursery:	
Beds Set Up & Staffed	56	Health Maintenance	Yes		verage Beds Us	ed	0	Bassi		10
Discharges	2,315	Organization (HMO)	169		ischarges		0	Total		446
Inpatient Days	11,701	Preferred Provider		lr	npatient Days		0	Newb	orn Days	905
			Ves							

Yes

Organization (PPO)

### 322 Marshfield Medical Center - Eau Claire

Eau Claire, WI 54701

·		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	41	1,572	8,957	59.9%	24.5	5.7
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	5	0	0	0	0.0%	0.0	0.0
Hospice	5	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	8	458	995	34.1%	2.7	2.2
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	7	285	1,749	68.5%	4.8	6.1
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	6	0	6.0	Surgical Personnel	26	10	26.8
Physicians & Dentists	60	33	68.7	Radiological Services Personnel	27	18	34.1
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	11	5	11.7
Dental Hygienists	0	0	0.0	Occupational Therapists	3	4	5.7
Registered Nurses	204	120	239.7	Occupational Therapy Assistants/Aides	1	1	1.1
Certified Nurse Midwives	6	0	6.0	Physical Therapists	8	7	13.0
Licensed Practical Nurses	5	5	7.6	Physical Therapy Assistants/Aides	2	1	2.3
Ancillary Nursing Personnel	13	49	25.6	Recreational Therapists	0	0	0.0
Physician Assistants	13	3	14.6	Dietitians & Nutritionists	1	4	3.3
Nurse Practitioners	26	4	27.0	Psychologists	0	0	0.0
Certified Registered Nurse Anesthetists	11	9	11.2	Social Workers	1	1	1.8
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals	163	69	190.9
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel	117	34	126.9
Pharmacy Personnel	26	18	31.5				
Clinical Laboratory Personnel	23	4	24.8		Total 798	427	936.1

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 322 Marshfield Medical Center - Eau Claire

Eau Claire, WI 54701	Luu Ciulio		All GMS Hos	spitals	Analysis Are	а	Volume Gr	oup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	5A Value	Ratio	6 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$311,966,387	47.7%	48.2%	0.99	51.7%	0.92	44.9%	1.06	50.2%	0.95
Medical Assistance	\$94,176,557	14.4%	14.2%	1.01	12.2%	1.18	18.0%	0.80	13.1%	1.10
Commercial	\$207,441,360	31.7%	32.4%	0.98	31.5%	1.01	32.5%	0.97	30.4%	1.04
All Other	\$41,005,710	6.3%	5.2%	1.20	4.7%	1.34	4.6%	1.38	6.3%	1.00
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$219,391,038	33.5%	37.1%	0.90	34.8%	0.96	35.8%	0.94	37.4%	0.90
Medical Assistance	\$81,656,255	12.5%	11.2%	1.12	8.8%	1.41	14.0%	0.89	11.1%	1.12
Commercial	\$90,024,211	13.8%	14.9%	0.92	10.5%	1.31	13.9%	0.99	11.4%	1.21
Charity Care	-\$250,256	0.0%	0.7%	N/A	0.4%	N/A	0.5%	N/A	0.5%	N/A
Bad Debt	\$7,998,195	1.2%	0.8%	1.44	1.1%	1.07	0.8%	1.47	0.9%	1.36
All Other	\$28,835,884	4.4%	3.1%	1.41	3.0%	1.45	2.9%	1.53	4.7%	0.95
Total Deductions	\$427,655,328	65.3%	67.9%	0.96	58.7%	1.11	67.9%	0.96	65.9%	0.99
Other Revenue & Net Gains of										
Other Revenue as % of Total		0.3%	6.4%	0.05	4.2%	0.07	6.1%	0.05	0.3%	0.93
Net Gains/Losses as % of N	let Income	0.0%	11.1%	N/A	33.8%	N/A	10.0%	N/A	0.0%	N/A
Expenses as % of Total Expe										
Salary/Fringe Benefits	\$100,102,976	40.2%	41.6%	0.97	48.8%	0.82	43.9%	0.92	42.0%	0.96
Supplies & Services	\$137,976,626	55.4%	52.7%	1.05	46.5%	1.19	49.1%	1.13	53.6%	1.03
Capital Component	\$10,903,664	4.4%	5.7%	0.76	4.7%	0.93	6.9%	0.63	4.4%	1.00
Fiscal Statistics										
Operating Margin (%)		-9.4%	6.4%	N/A	4.9%	N/A	7.1%	N/A	-20.8%	0.45
Total Hospital Net Income (9	%)	-9.4%	7.1%	N/A	7.2%	N/A	7.8%	N/A	-20.8%	0.45
Return on Equity (%)	,	-0.7%	3.1%	N/A	1.3%	N/A	2.1%	N/A	-1.5%	0.51
Current Ratio		0.9	2.9	0.31	1.1	0.79	2.2	0.40	1.5	0.59
Days in Net Patient Account	s Receivable	435.3	85.9	5.07	210.1	2.07	119.9	3.63	569.7	0.76
Average Payment Period		1,036.4	125.5	8.26	460.7	2.25	229.7	4.51	599.3	1.73
Equity Financing (%)		31.3%	57.8%	0.54	38.6%	0.81	53.3%	0.59	37.8%	0.83
Long-Term Debt to Equity R	atio	1.3	0.4	3.31	0.9	1.42	0.5	2.65	1.2	1.09
Times Interest Earned		0.0	12.0	N/A	22.9	N/A	9.1	N/A	0.0	N/A
Total Asset Turnover		0.1	0.4	0.18	0.2	0.45	0.3	0.30	0.1	1.13
Average Age of Plant (Years	s)	91.3	19.6	4.66	56.0	1.63	25.3	3.61	81.4	1.12
Increase (Decrease) Total N		7.7%	3.9%	1.94	7.4%	1.03	4.1%	1.87	-6.4%	N/A
Outpatient Gross Revenue (		86.4%	67.6%	1.28	76.6%	1.13	71.5%	1.21	84.1%	1.03
Net Revenue Statistics	•									
Inpatient Net Revenue per D	Discharge	\$13,747	\$19,469	0.71	\$17,024	0.81	\$18,306	0.75	\$15,186	0.91
Inpatient Net Revenue per D		\$2,692	\$3,859	0.70	\$3,633	0.74	\$3,976	0.68	\$2,829	0.95
Outpatient Net Revenue per	-	\$1,004	\$875	1.15	\$979	1.03	\$752	1.34	\$886	1.13
Income Stat		:		sets		:		-	d Balances	
Gross Patient Revenue (GPR)	\$654,590,014	Cash & Ca	sh Equivalents		-\$12,808,371	Curre	nt Liabilities		\$676	,370,414
Less Deductions	\$427,655,328		Receivables		\$270,627,028		Term Debt			,290,701
Net Patient Revenue	\$226,934,686	Other Rece			\$219,577,908		Liabilities			,289,257
Plus Other Revenue	\$698,730	1			, , ,		ototal			,950,372
Total Revenue	\$227,633,417	Land, Build	lings & Equipmen	t (Net)	\$1,113,004,986	:			,,,,,,,,	. ,-
Less Expenses	\$248,983,267	Other Asse		` '	\$1,293,275,930	Unres	stricted Fund Ba	lance	\$903	3,727,111
Non-Operating Gains/Losses	\$0	:			, , , -,		icted Fund Balaı			,027,856
Net Income	-\$21,349,851	Total Asset	S		\$2,883,677,481		Liabilities & Fun			,677,483
	,= .,= .,,,,,,,				. , , ,				<b>+</b> =, <b>300</b>	, ,

### 029 Mayo Clinic Health System - Eau Claire

1221 Whipple Street Eau Claire, WI 54703 715-838-3311

Fiscal Year: Type:

01/01 to 12/31 GMS

General Medical & Surgical

County: Analysis Area: Eau Claire West Central (5A)

Volume Group:

Control:	Other Not-For-Profit
Control.	Other Hot I of I folit

		All GMS Ho	spitals	Analysis	Area	Volume G	roup	FY 2023 vs	. 2022
				5A		7			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	85.2%	61.5%	1.39	56.8%	1.50	75.8%	1.12	88.3%	0.96
Obstetrics	33.2%	41.1%	0.81	34.7%	0.22	51.5%	0.64	29.8%	1.11
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	55.6%	N/A	0.0%	N/A
Total Hospital	76.9%	61.6%	1.25	54.3%	1.42	70.4%	1.09	76.0%	1.01
Average Census (Patients)									
Adult Medical-Surgical	96.2	24.9	3.86	12.6	7.64	100.5	0.96	87.4	1.10
Obstetrics	7.6	5.0	1.52	2.6	2.93	13.4	0.57	6.9	1.11
Pediatrics	0.0	1.7	N/A	0.0	N/A	4.8	N/A	0.0	N/A
Total Hospital	146.1	44.9	3.25	18.5	7.88	190.9	0.77	132.2	1.11
Average Length of Stay (Days)									
Adult Medical-Surgical	4.7	4.5	1.03	4.3	1.09	4.8	0.97	4.9	0.96
Obstetrics	2.3	2.4	0.96	2.3	1.02	2.5	0.93	2.3	0.99
Pediatrics	0.0	3.8	N/A	0.0	N/A	4.2	N/A	0.0	N/A
Total Hospital	4.8	4.9	1.00	4.4	1.10	5.2	0.93	5.0	0.97
Surgical Operations									
Inpatient	2,779	989	2.81	358	7.77	3,644	0.76	2,366	1.17
Outpatient	7,216	4,208	1.71	2,715	2.66	11,922	0.61	6,518	1.11
Inpatient as % of All Surgeries	27.8%	19.0%	1.46	11.6%	2.39	23.4%	1.19	26.6%	1.04
Outpatient Visits									
Non-Emergency Visits	420,849	131,799	3.19	80,185	5.25	419,931	1.00	408,707	1.03
Emergency Visits	37,253	16,822	2.21	8,854	4.21	42,605	0.87	36,456	1.02
Full-Time Equivalents (FTEs)									
Administrators	49.0	17.5	2.80	10.4	4.72	59.1	0.83	53.4	0.92
Nurses, Licensed	1,034.0	232.9	4.44	132.4	7.81	886.0	1.17	866.9	1.19
Ancillary Nursing Personnel	155.9	42.6	3.66	20.9	7.45	175.9	0.89	120.2	1.30
All Other Personnel	2,196.8	453.0	4.85	273.9	8.02	1,728.4	1.27	2,220.8	0.99
Total FTEs	3,435.6	746.0	4.61	437.6	7.85	2,849.5	1.21	3,261.2	1.05
FTEs per 100 Patient Census (Adjusted)									
Administrators	11.4	12.3	0.93	13.2	0.87	11.2	1.02	13.1	0.87
Nurses, Licensed	240.9	163.8	1.47	167.9	1.43	167.8	1.44	212.3	1.13
Ancillary Nursing Personnel	36.3	30.0	1.21	26.5	1.37	33.3	1.09	29.4	1.23
All Other Personnel	511.8	318.6	1.61	347.5	1.47	327.4	1.56	543.8	0.94
Total FTEs	800.4	524.6	1.53	555.1	1.44	539.8	1.48	798.6	1.00
Total Hospital:	Contract with:	·		care-certified S			Newborn	Nursery:	
Beds Set Up & Staffed 190	Health Maintenance	V	A	verage Beds Us	ed	0	Bassir		10
Discharges 11,019	Organization (HMO	) Yes		ischarges		0	Total E	Births 1,1	141

Discharges 11,019 Inpatient Days 53,335

Organization (HMO) Preferred Provider Organization (PPO)

Yes

Discharges Inpatient Days 0 Total Births 1,141 0 Newborn Days 1,890

# **029 Mayo Clinic Health System - Eau Claire** Eau Claire, WI 54703

,		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	113	7,498	35,122	85.2%	96.2	4.7
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	2	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	23	1,198	2,786	33.2%	7.6	2.3
Psychiatric	1	24	1,196	5,862	66.9%	16.1	4.9
Alcoholism/chemical dependency	2	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	15	340	4,540	82.9%	12.4	13.4
Step-Down (Special Care)	1	12	688	4,105	93.7%	11.2	6.0
Neonatal Intensive/Intermediate Care	1	3	99	920	84.0%	2.5	9.3
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	3	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Nu	mber	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full	-Time	Part-Time	FTE
Administrators/Assistant Administrators	49	0	49.0	Surgical Personnel		37	52	73.0
Physicians & Dentists	218	39	234.0	Radiological Services Personnel		39	69	89.0
Medical & Dental Residents	16	0	16.0	Respiratory Therapists		25	28	40.5
Dental Hygienists	0	0	0.0	Occupational Therapists		11	8	15.7
Registered Nurses	265	837	863.2	Occupational Therapy Assistants/Aides		1	0	1.0
Certified Nurse Midwives	8	1	8.8	Physical Therapists		22	20	35.8
Licensed Practical Nurses	13	37	36.9	Physical Therapy Assistants/Aides		4	10	8.7
Ancillary Nursing Personnel	41	214	155.9	Recreational Therapists		5	6	9.3
Physician Assistants	44	25	59.0	Dietitians & Nutritionists		5	16	16.0
Nurse Practitioners	69	42	93.5	Psychologists		3	0	3.0
Certified Registered Nurse Anesthetists	19	15	29.1	Social Workers		42	27	61.3
Clinical Nurse Specialists	2	1	2.5	All Other Health Professionals	5	31	154	634.0
Health Info Mgmt-Administrators/Technicians	77	12	87.9	All Other Personnel	4	15	179	533.2
Pharmacy Personnel	73	62	111.0					
Clinical Laboratory Personnel	50	29	73.2		Total 2,1	27	1,960	3,435.6

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 029 Mayo Clinic Health System - Eau Claire

Eau Claire, WI 54703	Luu Giuno		All GMS Ho	ospitals	Analysis A	rea	Volume G	Group	FY 2023 v	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	5A Value	Ratio	7 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$1,143,840,973	56.5%	48.2%	1.17	51.7%	1.09	48.7%	1.16	55.2%	1.02
Medical Assistance	\$198,752,803	9.8%	14.2%	0.69	12.2%	0.81	13.0%	0.76	10.0%	0.98
Commercial	\$601,870,632	29.7%	32.4%	0.92	31.5%	0.94	32.4%	0.92	31.7%	0.94
All Other	\$80,301,407	4.0%	5.2%	0.76	4.7%	0.85	5.9%	0.67	3.1%	1.29
Deductions as % of Total Gro										
Medicare	\$862,349,797	42.6%	37.1%	1.15	34.8%	1.22	38.0%	1.12	41.2%	1.03
Medical Assistance	\$154,056,750	7.6%	11.2%	0.68	8.8%	0.86	10.4%	0.73	7.8%	0.97
Commercial	\$182,400,493	9.0%	14.9%	0.60	10.5%	0.86	15.8%	0.57	9.9%	0.91
Charity Care	\$9,049,136	0.4%	0.7%	0.61	0.4%	1.19	0.8%	0.56	0.4%	1.21
Bad Debt	\$19,723,032	1.0%	0.8%	1.15	1.1%	0.85	0.8%	1.26	0.7%	1.50
All Other	\$50,524,177	2.5%	3.1%	0.80	3.0%	0.82	3.4%	0.74	1.8%	1.38
Total Deductions	\$1,278,103,385	63.1%	67.9%	0.93	58.7%	1.08	69.2%	0.91	61.8%	1.02
Other Revenue & Net Gains o						!			01.070	!!!
Other Revenue as % of Total		6.4%	6.4%	1.00	4.2%	1.53	7.4%	0.87	6.0%	1.07
Net Gains/Losses as % of N		26.5%	11.1%	2.39	33.8%	0.78	7.6%	3.50	4,277.0%	0.01
Expenses as % of Total Expe		20.570		2.59		0.7.0	1.070		4,211.070	
Salary/Fringe Benefits	\$454,355,650;	59.8%	41.6%	1.44	48.8%	1.23	40.0%	1.50	60.2%	0.99
			52.7%			0.79			36.2%	
Supplies & Services	\$280,117,881;	36.9%		0.70	46.5%		54.9%	0.67		1.02
Capital Component	\$24,700,202;	3.3%	5.7%	0.57	4.7%	0.69	5.1%	0.64	3.6%	0.90
Fiscal Statistics		4.00/	0.40/	0.70	4.00/	0.00	F 00/	0.00	4.40/	NI/A
Operating Margin (%)	V.)	4.8%	6.4%	0.76	4.9%	0.99	5.8%	0.83	-1.1%	N/A
Total Hospital Net Income (9	<b>%</b> )	6.4%	7.1%	0.91	7.2%	0.90	6.3%	1.03	0.0%	251.37
Return on Equity (%)		9.9%	3.1%	3.23	1.3%	7.57	4.7%	2.12	0.0%	238.91
Current Ratio	5	29.1	2.9	10.12	1.1	25.81	5.7	5.12	2.4	12.05
Days in Net Patient Account	s Receivable	45.4	85.9	0.53	210.1	0.22	57.7	0.79	42.2	1.08
Average Payment Period		4.7	125.5	0.04	460.7	0.01	46.2	0.10	45.6	0.10
Equity Financing (%)		55.2%	57.8%	0.96	38.6%	1.43	72.7%	0.76	56.9%	0.97
Long-Term Debt to Equity R	atio	0.0	0.4	N/A	0.9	N/A	0.2	N/A	0.0	N/A
Times Interest Earned		3,041.1	12.0	252.73	22.9	132.52	12.2	248.47	3.5	871.38
Total Asset Turnover		1.5	0.4	3.53	0.2	8.51	0.7	2.04	1.6	0.94
Average Age of Plant (Years		17.2	19.6	0.88	56.0	0.31	13.4	1.28	16.5	1.04
Increase (Decrease) Total N		10.4%	3.9%	2.63	7.4%	1.40	3.5%	2.99	0.8%	13.63
Outpatient Gross Revenue (	% of Total GPR)	66.6%	67.6%	0.99	76.6%	0.87	62.1%	1.07	68.4%	0.97
Net Revenue Statistics										
Inpatient Net Revenue per D	Discharge	\$22,754	\$19,469	1.17	\$17,024	1.34	\$22,156	1.03	\$21,171	1.07
Inpatient Net Revenue per D		\$4,796	\$3,859	1.24	\$3,633	1.32	\$4,083	1.17	\$4,330	1.11
Outpatient Net Revenue per	· Visit	\$1,126	\$875	1.29	\$979	1.15	\$987	1.14	\$1,088	1.03
Income Stat	ement		Α	ssets			Liabi	lities & Fun	d Balances	
Gross Patient Revenue (GPR)	\$2,024,765,815	Cash & Ca	sh Equivalents		\$6,39	5 : Curre	nt Liabilities			9,482,232
Less Deductions	\$1,278,103,385		t Receivables		\$92,891,738		Term Debt		·	\$0
Net Patient Revenue	\$746,662,430	Other Rece			\$3,431,633		Liabilities		\$22	7,492,475
Plus Other Revenue	\$50,931,097				+ 3, .0.,000		ototal			6,974,707
Total Revenue	\$797,593,527	Land Build	dings & Equipme	nt (Net)	\$196,345,636				ΨΖΟ	0,011,101
Less Expenses	\$759,173,733	Other Asse	•	(1.101)	\$236,433,099		stricted Fund B	alance	\$20	2,133,794
Non-Operating Gains/Losses	\$13,852,272				Ψ200, 400,000		icted Fund Bala			6,137,404
Net Income	\$52,272,066	Total Asset	te		\$529,108,50°		Liabilities & Fu			9,108,501
THE HIGOHIC	ΨυΖ,Ζ1Ζ,000	I Utal Asset			ψυΖυ, 100,00	i iolai	LIUDIIIIUGS & FU	na Dalance	ψυΖ	5, 100,501

030 Sacred Heart Hospital

900 West Clairemont Avenue

Eau Claire, WI 54701

715-839-4121

Fiscal Year: Type:

Control:

07/01 to 06/30

GMS General Medical & Surgical

Religious Organization

County: Analysis Area: Eau Claire West Central (5A)

Vol

olume	Group:	5

710-000-4121		All GMS Ho		Analysis.		Volume G	roup	FY 2023 vs	s. 2022
				5A		5	'		
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	84.2%	61.5%	1.37	56.8%	1.48	54.8%	1.54	72.5%	1.16
Obstetrics	45.3%	41.1%	1.10	34.7%	0.20	34.5%	1.31	30.4%	1.49
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	58.8%	61.6%	0.95	54.3%	1.08	59.6%	0.99	59.2%	0.99
Average Census (Patients)	50.5	24.2		40.0		45.0	0.40	50.0	
Adult Medical-Surgical	50.5	24.9	2.03	12.6	4.01	15.8	3.19	58.0	0.87
Obstetrics	6.8	5.0	1.36	2.6	2.61	2.9	2.32	4.6	1.49
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	84.1	44.9	1.87	18.5	4.54	29.6	2.84	96.0	0.88
Average Length of Stay (Days)									
Adult Medical-Surgical	4.5	4.5	1.00	4.3	1.05	4.2	1.09	5.6	0.80
Obstetrics	3.1	2.4	1.26	2.3	1.34	2.3	1.32	2.1	1.44
Pediatrics	0.0	3.8	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	4.9	4.9	1.00	4.4	1.10	4.4	1.11	5.7	0.85
Surgical Operations									
Inpatient	1,140	989	1.15	358	3.19	409	2.79	1,105	1.03
Outpatient	2,108	4,208	0.50	2,715	0.78	2,735	0.77	1,855	1.14
Inpatient as % of All Surgeries	35.1%	19.0%	1.84	11.6%	3.02	13.0%	2.70	37.3%	0.94
Outpatient Visits									
Non-Emergency Visits	67,191	131,799	0.51	80,185	0.84	92,528	0.73	64,401	1.04
Emergency Visits	13,382	16,822	0.80	8,854	1.51	17,976	0.74	12,945	1.03
Full-Time Equivalents (FTEs)									
Administrators	23.5	17.5	1.34	10.4	2.26	12.7	1.84	33.7	0.70
Nurses, Licensed	231.6	232.9	0.99	132.4	1.75	137.2	1.69	241.1	0.96
Ancillary Nursing Personnel	53.0	42.6	1.24	20.9	2.53	29.9	1.77	66.0	0.80
All Other Personnel	299.0	453.0	0.66	273.9	1.09	239.1	1.25	332.2	0.90
Total FTEs	607.1	746.0	0.81	437.6	1.39	418.9	1.45	673.1	0.90
FTEs per 100 Patient Census (Adjusted)									
Administrators	14.7	12.3	1.19	13.2	1.11	10.9	1.35	20.1	0.73
Nurses, Licensed	144.9	163.8	0.88	167.9	0.86	117.7	1.23	143.5	1.01
Ancillary Nursing Personnel	33.1	30.0	1.11	26.5	1.25	25.6	1.29	39.3	0.84
All Other Personnel	187.0	318.6	0.59	347.5	0.54	205.0	0.91	197.7	0.95
Total FTEs	379.7	524.6	0.72	555.1	0.68	359.2	1.06	400.5	0.95
Total Hospital:	Contract with:		Medic	care-certified S	wing Beds:		Newborn	Nursery:	
Beds Set Up & Staffed 143	Health Maintenance	)	A۱	erage Beds Us	ed	0	Bassir	nets	20

Beds Set Up & Staffed 143 6,319 Discharges Inpatient Days 30,703

Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

Yes Yes Average Beds Used Discharges Inpatient Days

Bassinets 20 0 **Total Births** 783 0 Newborn Days 1,484

# **030 Sacred Heart Hospital** Eau Claire, WI 54701

,		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	60	4,073	18,429	84.2%	50.5	4.5
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	1	24	101	1,230	14.0%	3.4	12.2
Hospice	5	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	15	810	2,480	45.3%	6.8	3.1
Psychiatric	1	26	1,005	5,402	56.9%	14.8	5.4
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	18	330	3,162	48.1%	8.7	9.6
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	2	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	2	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	2	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	18	8	23.5	Surgical Personnel		9	9	13.8
Physicians & Dentists	2	0	2.0	Radiological Services Personnel		12	19	25.2
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		6	9	11.2
Dental Hygienists	0	0	0.0	Occupational Therapists		5	5	7.0
Registered Nurses	136	138	230.2	Occupational Therapy Assistants/Aides		1	1	1.4
Certified Nurse Midwives	0	0	0.0	Physical Therapists		6	11	12.9
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		5	3	6.2
Ancillary Nursing Personnel	12	82	53.0	Recreational Therapists		0	1	0.6
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		3	3	6.0
Nurse Practitioners	1	2	1.5	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		2	0	2.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		29	25	46.7
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		76	32	95.6
Pharmacy Personnel	23	6	26.2					
Clinical Laboratory Personnel	25	13	32.8		Total	372	379	607.1

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

### 030 Sacred Heart Hospital

Eau Claire, WI 54701			All GMS Ho	spitals	Analysis Are	ea	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	5A Value	Ratio	5 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total G	Fross Patient Revenue									
Medicare	\$237,355,233	49.5%	48.2%	1.03	51.7%	0.96	51.3%	0.96	50.3%	0.98
Medical Assistance	\$78,361,231	16.3%	14.2%	1.15	12.2%	1.34	15.3%	1.07	15.0%	1.09
Commercial	\$126,123,484	26.3%	32.4%	0.81	31.5%	0.83	29.5%	0.89	26.7%	0.99
All Other	\$37,713,699	7.9%	5.2%	1.50	4.7%	1.69	3.8%	2.06	8.1%	0.98
Deductions as % of Total Gros										
Medicare	\$174,445,410	36.4%	37.1%	0.98	34.8%	1.04	39.7%	0.92	36.7%	0.99
Medical Assistance	\$56,395,984	11.8%	11.2%	1.05	8.8%	1.33	12.1%	0.97	10.5%	1.12
Commercial	\$44,704,776	9.3%	14.9%	0.62	10.5%	0.89	13.1%	0.71	8.9%	1.05
Charity Care	\$1,602,689	0.3%	0.7%	0.46	0.4%	0.89	0.8%	0.41	0.8%	0.41
Bad Debt	\$4,711,602	1.0%	0.8%	1.16	1.1%	0.86	1.2%	0.83	0.9%	1.08
All Other	\$27,600,184	5.8%	3.1%	1.84	3.0%	1.89	2.2%	2.57	6.0%	0.96
Total Deductions	\$309,460,645	64.5%	67.9%	0.95	58.7%	1.10	69.2%	0.93	63.8%	1.01
Other Revenue & Net Gains or		9 9				: : : : •	· · · · · · · • • · · · · · · · · · · ·			
Other Revenue as % of Total		0.4%	6.4%	0.06	4.2%	0.09	3.8%	0.10	3.8%	0.11
Net Gains/Losses as % of Ne		137.9%	11.1%	12.46	33.8%	4.08	15.2%	9.05	63.0%	2.19
Expenses as % of Total Expense						: 1.9.9				
Salary/Fringe Benefits	\$49,025,160	27.6%	41.6%	0.66	48.8%	0.57	40.1%	0.69	32.5%	0.85
Supplies & Services	\$116,998,206;	65.9%	52.7%	1.25	46.5%	1.42	54.4%	1.21	61.0%	1.08
Capital Component	\$11,605,018;	6.5%	5.7%	1.14	4.7%	1.39	5.5%	1.19	6.6%	1.00
Fiscal Statistics	φ.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,						9.9.79	! : !		!!
Operating Margin (%)		-4.0%	6.4%	N/A	4.9%	N/A	5.0%	N/A	-13.6%	0.30
Total Hospital Net Income (%	)	9.2%	7.1%	1.30	7.2%	1.29	5.8%	1.59	-47.9%	N/A
Return on Equity (%)	,	2.8%	3.1%	0.91	1.3%	2.13	2.3%	1.20	-9.4%	N/A
Current Ratio		2.3	2.9	0.81	1.1	2.07	2.8	0.83	1.0	2.36
Days in Net Patient Accounts	Receivable	54.6	85.9	0.64	210.1	0.26	86.5	0.63	54.3	1.01
Average Payment Period	rtocorvabio	36.8	125.5	0.29	460.7	0.08	128.9	0.29	77.5	0.48
Equity Financing (%)		93.2%	57.8%	1.61	38.6%	2.41	62.5%	1.49	89.5%	1.04
Long-Term Debt to Equity Ra	tio	0.0	0.4	0.11	0.9	0.05	0.3	0.14	0.0	0.88
Times Interest Earned		24.5	12.0	2.03	22.9	1.07	12.9	1.89	-109.0	N/A
Total Asset Turnover		0.3	0.4	0.61	0.2	1.48	0.4	0.67	0.3	1.03
Average Age of Plant (Years)		21.3	19.6	1.09	56.0	0.38	21.5	0.99	20.2	1.06
Increase (Decrease) Total Ne		5.3%	3.9%	1.36	7.4%	0.72	0.2%	28.01	-2.2%	N/A
Outpatient Gross Revenue (%		47.3%	67.6%	0.70	76.6%	0.62	74.2%	0.64	42.9%	1.10
Net Revenue Statistics				0.10	70.070		17.270		72.070	
Inpatient Net Revenue per Di	scharge	\$14,863	\$19,469	0.76	\$17,024	0.87	\$12,524	1.19	\$15,743	0.94
Inpatient Net Revenue per Da		\$3,056	\$3,859	0.79	\$3,633	0.84	\$2,770	1.10	\$2,741	1.11
Outpatient Net Revenue per V		\$1.004	\$875	1.15	\$979	1.03	\$766	1.31	\$899	1.12
Income State		ψ1,00-	*		ΨΟΙΟ	; 1.00	*		*	1.12
	ment \$479,553,647	Cook & Co		sets	¢25 547	Curro	nt Liabilities	ities & Fun	d Balances	7 000 060
Gross Patient Revenue (GPR)			sh Equivalents		\$25,547					7,000,062
Less Deductions Net Patient Revenue	\$309,460,645	Other Rece	t Receivables		\$25,437,102		Term Debt			3,449,970 1,078,301
Plus Other Revenue	\$170,093,002	Unier Rece	EIVADI <del>C</del> S		\$1,346,704		Liabilities			1,078,301
	\$676,388 \$170,760,300	Lond Puils	lingo 9 Egyirmon	ot (Nlot)	¢04 060 00E	Sub	total		<b>\$44</b>	1,528,333
Total Revenue	\$170,769,390		dings & Equipmer	ii (IN <del>C</del> I)	\$84,968,905	Unres	stricted Fund Ba	lanco	<b>¢</b> 606	\$ 550 000
Less Expenses	\$177,628,384	Other Asse	:15		\$539,300,998				\$000	3,550,922 \$0
Non-Operating Gains/Losses	\$24,962,181	Total Asset			<b>¢654 070 050</b>		icted Fund Bala		<b>ФО</b> Е4	\$0 1.070.255
Net Income	\$18,103,187	Total Asset	.S		\$651,079,256	iotal	Liabilities & Fur	iu Baiance	\$651	1,079,255

# 031 Edgerton Hospital and Health Services

11101 N. Sherman Rd Edgerton, WI 53534 608-884-3441 Fiscal Year: (Type:

01/01 to 12/31 GMS County: Analysis Area: Rock Southern (1)

Volume Group: 1

Control:

Critical Access Hospital Other Not-For-Profit

000-004-3441			Contro	л. <u>О</u>	lilei Not-For-Fit	лі (				
			All GMS Ho	spitals	Analysis	Area	Volume G	roup	FY 2023 vs	s. 2022
				•	1		1	,		
Selected Utilization Statistics		FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)										
Adult Medical-Surgical		8.1%	61.5%	0.13	59.9%	0.14	13.7%	0.59	10.3%	0.79
Obstetrics		0.0%	41.1%	N/A	39.5%	N/A	0.0%	N/A	0.0%	N/A
Pediatrics		0.0%	67.0%	N/A	66.9%	N/A	95.3%	N/A	0.0%	N/A
Total Hospital		8.1%	61.6%	0.13	61.8%	0.13	19.0%	0.43	10.3%	0.79
Average Census (Patients)										
Adult Medical-Surgical		1.3	24.9	0.05	26.8	0.05	1.7	0.77	1.6	0.79
Obstetrics		0.0	5.0	N/A	4.5	N/A	0.0	N/A	0.0	N/A
Pediatrics		0.0	1.7	N/A	2.8	N/A	0.3	N/A	0.0	N/A
Total Hospital		1.3	44.9	0.03	55.6	0.02	2.5	0.53	1.6	0.79
Average Length of Stay (Days)										
Adult Medical-Surgical		3.4	4.5	0.75	4.5	0.75	3.5	0.98	3.5	0.97
Obstetrics		0.0	2.4	N/A	2.6	N/A	0.0	N/A	0.0	N/A
Pediatrics		0.0	3.8	N/A	4.6	N/A	3.2	N/A	0.0	N/A
Total Hospital		3.4	4.9	0.69	5.1	0.66	4.4	0.76	3.5	0.96
Surgical Operations										
Inpatient		9	989	0.01	948	0.01	63	0.14	1	9.00
Outpatient		1,262	4,208	0.30	4,423	0.29	1,640	0.77	514	2.46
Inpatient as % of All Surgeries		0.7%	19.0%	0.04	17.6%	0.04	3.7%	0.19	0.2%	3.65
Outpatient Visits										
Non-Emergency Visits		28,971	131,799	0.22	185,542	0.16	15,186	1.91	27,103	1.07
Emergency Visits		4,065	16,822	0.24	18,373	0.22	3,910	1.04	1,855	2.19
Full-Time Equivalents (FTEs)										
Administrators		4.0	17.5	0.23	18.2	0.22	1.9	2.13	4.0	1.00
Nurses, Licensed		52.0	232.9	0.22	281.6	0.18	31.3	1.66	38.7	1.34
Ancillary Nursing Personnel		14.6	42.6	0.34	39.5	0.37	6.3	2.32	9.6	1.52
All Other Personnel		97.4	453.0	0.22	649.6	0.15	60.7	1.60	82.2	1.18
Total FTEs		168.1	746.0	0.23	989.0	0.17	100.2	1.68	134.6	1.25
FTEs per 100 Patient Census (A	djusted)									
Administrators		57.4	12.3	4.67	11.4	5.02	12.8	4.47	55.3	1.04
Nurses, Licensed		746.3	163.8	4.56	176.3	4.23	213.7	3.49	535.0	1.39
Ancillary Nursing Personnel		209.8	30.0	7.00	24.8	8.48	43.1	4.87	133.1	1.58
All Other Personnel		1,397.4	318.6	4.39	406.7	3.44	414.9	3.37	1,136.4	1.23
Total FTEs		2,410.9	524.6	4.60	619.1	3.89	684.6	3.52	1,859.8	1.30
Total Hospital:		Contract with:			care-certified S			Newborn	Nursery:	
Beds Set Up & Staffed	16	Health Maintenance	V	A	verage Beds Us	ed	6	Bassir	nets	0
Discharges	141	Organization (HMO	) Yes	D	ischarges		140	Total E	Births	0
Inpatient Days	474	Preferred Provider	•	In	patient Days		1,877	Newb	orn Days	0
		i iciciica i iovidei	. Ves							

Yes

Organization (PPO)

# **031 Edgerton Hospital and Health Services** Edgerton, WI 53534

•		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	16	139	474	8.1%	1.3	3.4
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	1	0	0	0	0.0%	0.0	0.0
Pediatric, acute	5	0	0	0	0.0%	0.0	0.0
Obstetrics	5	0	0	0	0.0%	0.0	0.0
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	5	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	4	0	4.0	Surgical Personnel		0	3	1.2
Physicians & Dentists	3	1	3.7	Radiological Services Personnel		4	10	9.4
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		1	3	2.7
Dental Hygienists	0	0	0.0	Occupational Therapists		1	2	1.7
Registered Nurses	27	26	40.9	Occupational Therapy Assistants/Aides		1	0	1.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		3	2	4.0
Licensed Practical Nurses	4	0	4.0	Physical Therapy Assistants/Aides		1	4	2.7
Ancillary Nursing Personnel	12	6	14.6	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	1	0.9
Nurse Practitioners	2	4	5.1	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	2	0	2.0	Social Workers		1	2	1.3
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		1	4	2.5
Health Info Mgmt-Administrators/Technicians	19	12	23.5	All Other Personnel		19	9	25.7
Pharmacy Personnel	4	4	5.5					
Clinical Laboratory Personnel	7	4	9.5		Total	118	97	168.1

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

# 031 Edgerton Hospital and Health Services

Edgerton, WI 53534	ann ochvices		All GMS Hos	spitals	Analysis Are	ea	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	1 Value	Ratio	1 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$29,141,687	52.0%	48.2%	1.08	43.0%	1.21	44.4%	1.17	55.9%	0.93
Medical Assistance	\$6,309,834	11.3%	14.2%	0.79	12.2%	0.93	14.1%	0.80	11.2%	1.00
Commercial	\$19,650,779	35.1%	32.4%	1.08	35.7%	0.98	37.2%	0.94	31.3%	1.12
All Other	\$928,987	1.7%	5.2%	0.32	9.2%	0.18	4.3%	0.39	1.6%	1.05
Deductions as % of Total Gro	oss Patient Revenue									
Medicare	\$14,937,698	26.7%	37.1%	0.72	33.3%	0.80	25.2%	1.06	27.6%	0.96
Medical Assistance	\$4,431,272	7.9%	11.2%	0.71	9.7%	0.81	10.0%	0.79	8.0%	0.98
Commercial	\$8,565,399	15.3%	14.9%	1.02	17.9%	0.85	12.1%	1.27	15.1%	1.02
Charity Care	\$11,759	0.0%	0.7%	0.03	0.6%	0.03	0.3%	0.06	0.0%	0.55
Bad Debt	\$502,361	0.9%	0.8%	1.06	0.9%	0.98	0.8%	1.08	1.5%	0.59
All Other	\$390,502	0.7%	3.1%	0.22	5.1%	0.14	3.5%	0.20	0.9%	0.77
Total Deductions	\$28,838,991	51.5%	67.9%	0.76	67.5%	0.76	51.9%	0.99	53.2%	0.97
Other Revenue & Net Gains of										
Other Revenue as % of Total	al Revenue	2.3%	6.4%	0.36	3.6%	0.63	3.9%	0.58	2.5%	0.92
Net Gains/Losses as % of N	Net Income	N/A	11.1%	N/A	53.3%	N/A	5.4%	N/A	176.3%	N/A
Expenses as % of Total Expe	enses									
Salary/Fringe Benefits	\$16,686,306	54.8%	41.6%	1.32	45.0%	1.22	47.1%	1.16	58.1%	0.94
Supplies & Services	\$10,913,246	35.8%	52.7%	0.68	48.7%	0.74	43.9%	0.82	31.6%	1.13
Capital Component	\$2,850,611	9.4%	5.7%	1.63	6.4%	1.47	9.0%	1.04	10.3%	0.91
Fiscal Statistics										
Operating Margin (%)		-9.4%	6.4%	N/A	3.7%	N/A	7.7%	N/A	-3.3%	2.84
Total Hospital Net Income (	%)	-3.7%	7.1%	N/A	7.7%	N/A	8.1%	N/A	4.0%	N/A
Return on Equity (%)		-3.8%	3.1%	N/A	3.8%	N/A	8.5%	N/A	3.9%	N/A
Current Ratio		1.3	2.9	0.45	3.0	0.42	2.4	0.53	2.0	0.64
Days in Net Patient Accoun	ts Receivable	59.9	85.9	0.70	65.9	0.91	60.0	1.00	54.8	1.09
Average Payment Period		82.0	125.5	0.65	98.2	0.83	45.4	1.80	62.3	1.31
Equity Financing (%)		13.8%	57.8%	0.24	50.5%	0.27	37.9%	0.36	17.6%	0.78
Long-Term Debt to Equity F	Ratio	4.2	0.4	10.74	0.4	10.03	1.0	4.09	3.8	1.12
Times Interest Earned		-0.3	12.0	N/A	9.1	N/A	7.3	N/A	2.3	N/A
Total Asset Turnover		1.0	0.4	2.28	0.5	2.04	1.0	0.93	0.9	1.08
Average Age of Plant (Year	s)	11.6	19.6	0.59	15.8	0.73	5.6	2.07	13.2	0.88
Increase (Decrease) Total N	Net Patient Revenue	16.5%	3.9%	4.20	7.9%	2.08	7.6%	2.19	-0.3%	N/A
Outpatient Gross Revenue	(% of Total GPR)	81.4%	67.6%	1.20	64.7%	1.26	83.4%	0.98	77.2%	1.05
Net Revenue Statistics										
Inpatient Net Revenue per I		\$18,024	\$19,469	0.93	\$21,761	0.83	\$20,257	0.89	\$15,305	1.18
Inpatient Net Revenue per I	Day	\$2,167	\$3,859	0.56	\$4,214	0.51	\$3,306	0.66	\$1,920	1.13
Outpatient Net Revenue pe	r Visit	\$672	\$875	0.77	\$819	0.82	\$992	0.68	\$662	1.02
Income Stat	tement		As	sets		:	Liabili	ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$56,031,286	Cash & Ca	sh Equivalents		\$2,523,511	Curre	nt Liabilities		\$6	6,493,511
Less Deductions	\$28,838,991	Net Patien	t Receivables		\$4,464,778	: Long-	Term Debt		\$16	5,544,667
Net Patient Revenue	\$27,192,295	Other Rece	eivables		\$488,811	Other	Liabilities		\$1	,598,919
Plus Other Revenue	\$634,055					Sub	ototal		\$24	1,637,097
Total Revenue	\$27,826,350	Land, Build	lings & Equipmer	nt (Net)	\$15,215,959	:				
Less Expenses	\$30,450,163	Other Asse	ets		\$5,878,120	Unres	stricted Fund Ba	lance	\$3	3,934,082
Non-Operating Gains/Losses	\$1,545,433	i				Restr	icted Fund Bala	nce		\$0
Net Income	-\$1,078,380	Total Asset	S		\$28,571,179	Total	Liabilities & Fun	d Balance	\$28	3,571,179

#### 032 Aurora Lakeland Medical Center

W3985 Cty Rd NN Elkhorn, WI 53121 262-741-2000 Fiscal Year: Type: 01/01 to 12/31 GMS County: Analysis Area: Walworth Southeastern (2A)

General Medical & Surgical

Control: Other Not-For-Profit

Volume Group: 5

		All GMS Ho	spitals	Analysis <i>i</i> 2A	Area	Volume G 5	roup	FY 2023 vs.	. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	41.9%	61.5%	0.68	63.8%	0.66	54.8%	0.77	52.4%	0.80
Obstetrics	26.5%	41.1%	0.65	44.7%	0.08	34.5%	0.77	25.1%	1.06
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	45.2%	61.6%	0.73	63.4%	0.71	59.6%	0.76	54.9%	0.82
Average Census (Patients)									
Adult Medical-Surgical	15.1	24.9	0.61	22.9	0.66	15.8	0.95	15.7	0.96
Obstetrics	3.7	5.0	0.74	5.1	0.73	2.9	1.26	3.5	1.06
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	28.0	44.9	0.62	42.7	0.66	29.6	0.95	31.3	0.90
Average Length of Stay (Days)									
Adult Medical-Surgical	3.8	4.5	0.84	4.3	0.88	4.2	0.92	4.3	0.89
Obstetrics	2.0	2.4	0.81	2.3	0.85	2.3	0.85	1.9	1.03
Pediatrics	0.0	3.8	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	3.7	4.9	0.76	4.5	0.82	4.4	0.84	4.2	0.87
Surgical Operations									
Inpatient	540	989	0.55	1,038	0.52	409	1.32	460	1.17
Outpatient	1,443	4,208	0.34	4,019	0.36	2,735	0.53	1,403	1.03
Inpatient as % of All Surgeries	27.2%	19.0%	1.43	20.5%	1.33	13.0%	2.09	24.7%	1.10
Outpatient Visits									
Non-Emergency Visits	65,468	131,799	0.50	117,094	0.56	92,528	0.71	60,607	1.08
Emergency Visits	16,425	16,822	0.98	18,746	0.88	17,976	0.91	15,741	1.04
Full-Time Equivalents (FTEs)									
Administrators	5.0	17.5	0.29	14.2	0.35	12.7	0.39	5.0	1.00
Nurses, Licensed	128.5	232.9	0.55	188.0	0.68	137.2	0.94	107.2	1.20
Ancillary Nursing Personnel	41.6	42.6	0.98	37.4	1.11	29.9	1.39	38.0	1.10
All Other Personnel	224.7	453.0	0.50	333.2	0.67	239.1	0.94	223.2	1.01
Total FTEs	399.8	746.0	0.54	572.8	0.70	418.9	0.95	373.4	1.07
FTEs per 100 Patient Census (Adjusted)									
Administrators	6.3	12.3	0.51	10.1	0.62	10.9	0.58	5.4	1.17
Nurses, Licensed	161.5	163.8	0.99	134.3	1.20	117.7	1.37	115.2	1.40
Ancillary Nursing Personnel	52.4	30.0	1.75	26.7	1.96	25.6	2.04	40.8	1.28
All Other Personnel	282.6	318.6	0.89	238.0	1.19	205.0	1.38	239.8	1.18
Total FTEs	502.8	524.6	0.96	409.2	1.23	359.2	1.40	401.1	1.25
	ntract with:			care-certified Sv	wina Beds:		Newborn	Nursery:	

Total Hospital:	
Beds Set Up & Staffed	62
Discharges	2,781
Inpatient Days	10.229

Dentract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

Yes E

dicare-certified Swing Beds:

Average Beds Used

Discharges

Inpatient Days

Newborn Nursery:

Bassinets

14

Total Births

659

Newborn Days

1,112

### 032 Aurora Lakeland Medical Center

Elkhorn, WI 53121

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	36	1,439	5,508	41.9%	15.1	3.8
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	2	0	58	195	0.0%	0.5	3.4
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	14	687	1,355	26.5%	3.7	2.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0		0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	12	501	2,855	65.2%	7.8	5.7
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	2	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	2	0	100	316	0.0%	0.9	3.2

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	5	0	5.0	Surgical Personnel		5	3	6.4
Physicians & Dentists	22	14	24.2	Radiological Services Personnel		9	11	12.4
Medical & Dental Residents	7	0	7.0	Respiratory Therapists		7	1	7.0
Dental Hygienists	0	0	0.0	Occupational Therapists		3	2	3.0
Registered Nurses	89	82	118.2	Occupational Therapy Assistants/Aides		0	1	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		2	1	2.0
Licensed Practical Nurses	3	0	3.0	Physical Therapy Assistants/Aides		1	0	1.0
Ancillary Nursing Personnel	27	38	41.6	Recreational Therapists		0	0	0.0
Physician Assistants	2	0	2.0	Dietitians & Nutritionists		1	1	1.0
Nurse Practitioners	6	3	7.3	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		1	2	2.3
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		17	4	17.5
Health Info Mgmt-Administrators/Technicians	2	5	5.5	All Other Personnel		73	32	87.5
Pharmacy Personnel	16	6	16.9					
Clinical Laboratory Personnel	11	7	13.6		Total	322	217	399.8

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 032 Aurora Lakeland Medical Center

Elkhorn, WI 53121			All GMS Ho	spitals	Analysis Are	а	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	2A Value	Ratio	5 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$155,850,348	50.0%	48.2%	1.04	53.0%	0.94	51.3%	0.97	50.8%	0.98
Medical Assistance	\$50,502,550	16.2%	14.2%	1.14	11.4%	1.42	15.3%	1.06	14.9%	1.09
Commercial	\$89,008,205	28.5%	32.4%	0.88	32.8%	0.87	29.5%	0.97	28.5%	1.00
All Other	\$16,607,169	5.3%	5.2%	1.02	2.8%	1.91	3.8%	1.40	5.8%	0.91
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$127,710,005	40.9%	37.1%	1.10	43.5%	0.94	39.7%	1.03	41.4%	0.99
Medical Assistance	\$40,170,586	12.9%	11.2%	1.15	9.4%	1.37	12.1%	1.06	11.9%	1.08
Commercial	\$40,479,487	13.0%	14.9%	0.87	15.9%	0.82	13.1%	0.99	12.7%	1.02
Charity Care	\$5,840,467	1.9%	0.7%	2.56	0.8%	2.28	0.8%	2.29	2.1%	0.89
Bad Debt	\$3,918,166	1.3%	0.8%	1.48	0.9%	1.40	1.2%	1.06	1.4%	0.92
All Other	\$6,828,412	2.2%	3.1%	0.70	1.8%	1.25	2.2%	0.98	2.4%	0.90
Total Deductions	\$224,947,123	72.1%	67.9%	1.06	72.2%	1.00	69.2%	1.04	71.9%	1.00
Other Revenue & Net Gains of		: =::::::::::::::::::::::::::::								
Other Revenue as % of Tota		1.7%	6.4%	0.27	4.3%	0.40	3.8%	0.44	0.3%	6.74
Net Gains/Losses as % of N		0.0%	11.1%	N/A	N/A	N/A	15.2%	N/A	0.1%	N/A
Expenses as % of Total Expe						: : : :				
Salary/Fringe Benefits	\$32,493,826	44.4%	41.6%	1.07	38.8%	1.15	40.1%	1.11	45.0%	0.99
Supplies & Services	\$35,653,957	48.7%	52.7%	0.92	53.3%	0.91	54.4%	0.90	48.0%	1.02
Capital Component	\$5,031,806	6.9%	5.7%	1.20	7.9%	0.87	5.5%	1.25	7.0%	0.98
Fiscal Statistics	φο,σοι,σοσί						9.9./9	! <del>!2</del> 9		
Operating Margin (%)		17.3%	6.4%	2.72	9.2%	1.89	5.0%	3.49	12.3%	1.40
Total Hospital Net Income (9	%)	17.3%	7.1%	2.44	8.1%	2.13	5.8%	2.98	12.4%	1.40
Return on Equity (%)	,,,,	5.7%	3.1%	1.86	4.9%	1.16	2.3%	2.46	3.7%	1.55
Current Ratio		36.2	2.9	12.61	12.4	2.93	2.8	12.94	32.3	1.12
Days in Net Patient Account	s Receivable	54.4	85.9	0.63	50.4	1.08	86.5	0.63	59.1	0.92
Average Payment Period	3 Receivable	27.7	125.5	0.22	31.3	0.88	128.9	0.00	31.3	0.88
Equity Financing (%)		97.9%	57.8%	1.70	85.9%	1.14	62.5%	1.57	95.0%	1.03
Long-Term Debt to Equity R	atio	0.0	0.4	0.00	0.1	0.02	0.3	0.00	0.0	0.76
Times Interest Earned	allo	18.2	12.0	1.51	8.8	2.06	12.9	1.41	11.8	1.55
Total Asset Turnover		0.3	0.4	0.77	0.6	0.54	0.4	0.83	0.3	1.10
Average Age of Plant (Years	•1	11.5	19.6	0.77	11.9	0.96	21.5	0.63	11.6	0.99
Increase (Decrease) Total N		4.1%	3.9%	1.04	0.8%	4.90	0.2%	21.42	0.4%	10.86
					68.7%					
Outpatient Gross Revenue (	% of Total GPR)	66.3%	67.6%	0.98	00.7%	0.96	74.2%	0.89	64.0%	1.04
Net Revenue Statistics	Nigoborgo	¢42.067	¢40.460	0.67	¢14 coo	0.00	¢40 E04	1 04	<b>#42.202</b>	0.00
Inpatient Net Revenue per I Inpatient Net Revenue per I		\$13,067 \$3,715	\$19,469	0.67 0.96	\$14,690	0.89	\$12,524	1.04	\$13,283	0.98
			\$3,859		\$3,206	1.16	\$2,770	1.34	\$2,947	1.26
Outpatient Net Revenue per		\$667	\$875	0.76	\$746	0.89	\$766	0.87	\$676	0.99
Income Stat				sets				ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$311,968,272		sh Equivalents		\$174,358,594		nt Liabilities			5,255,163
Less Deductions	\$224,947,123		Receivables		\$12,957,874		Term Debt		;	\$231,925
Net Patient Revenue	\$87,021,149	Other Rece	eivables		\$38,476		Liabilities			\$61,543
Plus Other Revenue	\$1,506,114				<b>4</b>	Sub	ototal		\$5	5,548,631
Total Revenue	\$88,527,265	The state of the s	ings & Equipmer	nt (Net)	\$78,899,168					
Less Expenses	\$73,179,589	Other Asse	ts		\$3,031,547		stricted Fund Ba		\$263	3,737,025
Non-Operating Gains/Losses	\$0						icted Fund Bala			\$0
Net Income	\$15,347,676	Total Asset	S		\$269,285,659	Total	Liabilities & Fun	d Balance	\$269	,285,656

### 034 SSM Health St Agnes Hospital

430 E Division, PO Box 385 Fond du Lac, WI 54935 920-929-2300

Fiscal Year: Type:

Control:

GMS

01/01 to 12/31

General Medical & Surgical

Religious Organization

County: Analysis Area: Fond du Lac Lake Winnebago (3)

Volume Group:

2023 3.3% 5.1% 0.0% 4.7% 52.6 6.7 0.0 78.9 4.2 2.7 0.0 4.3 ,184 6,947	Value 61.5% 41.1% 67.0% 61.6% 24.9 5.0 1.7 44.9 4.5 2.4 3.8 4.9	Ratio  1.11 0.85 N/A 1.05  2.11 1.33 N/A 1.76  0.92 1.10 N/A 0.88  1.20	3 Value  60.2% 34.1% 39.5% 57.4%  23.5 4.7 0.5 34.4  4.0 2.4 3.3 4.2	Ratio  1.13 0.20 N/A 1.13  2.24 1.41 N/A 2.29  1.03 1.13 N/A 1.02	7 Value  75.8% 51.5% 55.6% 70.4%  100.5 13.4 4.8 190.9  4.8 2.5 4.2 5.2	0.90 0.68 N/A 0.92 0.52 0.50 N/A 0.41 0.86 1.06 N/A 0.83	83.0% 0.0% 0.0% 50.6% 63.9 0.0 0.0 75.5 4.8 0.0 0.0 4.6	0.82 N/A N/A 1.28 0.82 N/A N/A 1.05 0.87 N/A N/A 0.92
8.3% 5.1% 0.0% 4.7% 52.6 6.7 0.0 78.9 4.2 2.7 0.0 4.3	61.5% 41.1% 67.0% 61.6% 24.9 5.0 1.7 44.9 4.5 2.4 3.8 4.9	1.11 0.85 N/A 1.05 2.11 1.33 N/A 1.76 0.92 1.10 N/A 0.88	60.2% 34.1% 39.5% 57.4% 23.5 4.7 0.5 34.4 4.0 2.4 3.3 4.2	1.13 0.20 N/A 1.13 2.24 1.41 N/A 2.29 1.03 1.13 N/A 1.02	75.8% 51.5% 55.6% 70.4% 100.5 13.4 4.8 190.9 4.8 2.5 4.2 5.2	0.90 0.68 N/A 0.92 0.52 0.50 N/A 0.41 0.86 1.06 N/A 0.83	83.0% 0.0% 0.0% 50.6% 63.9 0.0 0.0 75.5 4.8 0.0 0.0 4.6	0.82 N/A N/A 1.28 0.82 N/A 1.05 0.87 N/A N/A 0.92
5.1% 0.0% 4.7% 52.6 6.7 0.0 78.9 4.2 2.7 0.0 4.3	41.1% 67.0% 61.6% 24.9 5.0 1.7 44.9 4.5 2.4 3.8 4.9	0.85 N/A 1.05 2.11 1.33 N/A 1.76 0.92 1.10 N/A 0.88	34.1% 39.5% 57.4% 23.5 4.7 0.5 34.4 4.0 2.4 3.3 4.2	0.20 N/A 1.13 2.24 1.41 N/A 2.29 1.03 1.13 N/A 1.02	51.5% 55.6% 70.4% 100.5 13.4 4.8 190.9 4.8 2.5 4.2 5.2	0.68 N/A 0.92 0.52 0.50 N/A 0.41 0.86 1.06 N/A 0.83	0.0% 0.0% 50.6% 63.9 0.0 0.0 75.5 4.8 0.0 0.0 4.6	N/A N/A 1.28 0.82 N/A N/A 1.05 0.87 N/A N/A 0.92
5.1% 0.0% 4.7% 52.6 6.7 0.0 78.9 4.2 2.7 0.0 4.3	41.1% 67.0% 61.6% 24.9 5.0 1.7 44.9 4.5 2.4 3.8 4.9	0.85 N/A 1.05 2.11 1.33 N/A 1.76 0.92 1.10 N/A 0.88	34.1% 39.5% 57.4% 23.5 4.7 0.5 34.4 4.0 2.4 3.3 4.2	0.20 N/A 1.13 2.24 1.41 N/A 2.29 1.03 1.13 N/A 1.02	51.5% 55.6% 70.4% 100.5 13.4 4.8 190.9 4.8 2.5 4.2 5.2	0.68 N/A 0.92 0.52 0.50 N/A 0.41 0.86 1.06 N/A 0.83	0.0% 0.0% 50.6% 63.9 0.0 0.0 75.5 4.8 0.0 0.0 4.6	N/A N/A 1.28 0.82 N/A N/A 1.05 0.87 N/A N/A 0.92
0.0% 4.7% 52.6 6.7 0.0 78.9 4.2 2.7 0.0 4.3	67.0% 61.6% 24.9 5.0 1.7 44.9 4.5 2.4 3.8 4.9	N/A 1.05 2.11 1.33 N/A 1.76 0.92 1.10 N/A 0.88	39.5% 57.4% 23.5 4.7 0.5 34.4 4.0 2.4 3.3 4.2	N/A 1.13 2.24 1.41 N/A 2.29 1.03 1.13 N/A 1.02	55.6% 70.4% 100.5 13.4 4.8 190.9 4.8 2.5 4.2 5.2	N/A 0.92 0.52 0.50 N/A 0.41 0.86 1.06 N/A 0.83	0.0% 50.6% 63.9 0.0 0.0 75.5 4.8 0.0 0.0 4.6	N/A 1.28 0.82 N/A N/A 1.05 0.87 N/A N/A 0.92
4.7% 52.6 6.7 0.0 78.9 4.2 2.7 0.0 4.3	61.6% 24.9 5.0 1.7 44.9 4.5 2.4 3.8 4.9	1.05 2.11 1.33 N/A 1.76 0.92 1.10 N/A 0.88	57.4% 23.5 4.7 0.5 34.4 4.0 2.4 3.3 4.2	1.13 2.24 1.41 N/A 2.29 1.03 1.13 N/A 1.02	70.4% 100.5 13.4 4.8 190.9 4.8 2.5 4.2 5.2	0.92 0.52 0.50 N/A 0.41 0.86 1.06 N/A 0.83	50.6% 63.9 0.0 0.0 75.5 4.8 0.0 0.0 4.6	1.28 0.82 N/A N/A 1.05 0.87 N/A N/A 0.92
52.6 6.7 0.0 78.9 4.2 2.7 0.0 4.3	24.9 5.0 1.7 44.9 4.5 2.4 3.8 4.9	2.11 1.33 N/A 1.76 0.92 1.10 N/A 0.88	23.5 4.7 0.5 34.4 4.0 2.4 3.3 4.2	2.24 1.41 N/A 2.29 1.03 1.13 N/A 1.02	100.5 13.4 4.8 190.9 4.8 2.5 4.2 5.2	0.52 0.50 N/A 0.41 0.86 1.06 N/A 0.83	63.9 0.0 0.0 75.5 4.8 0.0 0.0 4.6	0.82 N/A N/A 1.05 0.87 N/A N/A
6.7 0.0 78.9 4.2 2.7 0.0 4.3	5.0 1.7 44.9 4.5 2.4 3.8 4.9	1.33 N/A 1.76 0.92 1.10 N/A 0.88	4.7 0.5 34.4 4.0 2.4 3.3 4.2	1.41 N/A 2.29 1.03 1.13 N/A 1.02	13.4 4.8 190.9 4.8 2.5 4.2 5.2	0.50 N/A 0.41 0.86 1.06 N/A 0.83	0.0 0.0 75.5 4.8 0.0 0.0 4.6	N/A N/A 1.05 0.87 N/A N/A 0.92
6.7 0.0 78.9 4.2 2.7 0.0 4.3	5.0 1.7 44.9 4.5 2.4 3.8 4.9	1.33 N/A 1.76 0.92 1.10 N/A 0.88	4.7 0.5 34.4 4.0 2.4 3.3 4.2	1.41 N/A 2.29 1.03 1.13 N/A 1.02	13.4 4.8 190.9 4.8 2.5 4.2 5.2	0.50 N/A 0.41 0.86 1.06 N/A 0.83	0.0 0.0 75.5 4.8 0.0 0.0 4.6	N/A N/A 1.05 0.87 N/A N/A 0.92
0.0 78.9 4.2 2.7 0.0 4.3	1.7 44.9 4.5 2.4 3.8 4.9	N/A 1.76 0.92 1.10 N/A 0.88	0.5 34.4 4.0 2.4 3.3 4.2	N/A 2.29 1.03 1.13 N/A 1.02	4.8 190.9 4.8 2.5 4.2 5.2	N/A 0.41 0.86 1.06 N/A 0.83	0.0 75.5 4.8 0.0 0.0 4.6	N/A 1.05 0.87 N/A N/A 0.92
78.9 4.2 2.7 0.0 4.3 ,184	44.9 4.5 2.4 3.8 4.9 989	1.76 0.92 1.10 N/A 0.88	34.4 4.0 2.4 3.3 4.2	2.29 1.03 1.13 N/A 1.02	190.9 4.8 2.5 4.2 5.2	0.41 0.86 1.06 N/A 0.83	75.5 4.8 0.0 0.0 4.6	1.05 0.87 N/A N/A 0.92
4.2 2.7 0.0 4.3	4.5 2.4 3.8 4.9	0.92 1.10 N/A 0.88	4.0 2.4 3.3 4.2	1.03 1.13 N/A 1.02	4.8 2.5 4.2 5.2	0.86 1.06 N/A 0.83	4.8 0.0 0.0 4.6	0.87 N/A N/A 0.92
2.7 0.0 4.3	2.4 3.8 4.9	1.10 N/A 0.88 1.20	2.4 3.3 4.2	1.13 N/A 1.02	2.5 4.2 5.2	1.06 N/A 0.83	0.0 0.0 4.6	N/A N/A 0.92
2.7 0.0 4.3	2.4 3.8 4.9	1.10 N/A 0.88 1.20	2.4 3.3 4.2	1.13 N/A 1.02	2.5 4.2 5.2	1.06 N/A 0.83	0.0 0.0 4.6	N/A N/A 0.92
0.0 4.3 ,184	3.8 4.9 989	N/A 0.88 1.20	3.3 4.2	N/A 1.02	4.2 5.2	N/A 0.83	0.0 4.6	N/A 0.92
,184	4.9 989	0.88 1.20	4.2	1.02	5.2	0.83	4.6	0.92
,184	989	1.20						
,			966	1 23	0.044			
,			966	1 23 1				
: 0/7 l	4 000				3,644	0.32	1,136	1.04
	4,208	1.65	5,983	1.16	11,922	0.58	6,943	1.00
1.6%	19.0%	0.77	13.9%	1.05	23.4%	0.62	14.1%	1.04
				4.00	440.004			
,257	131,799	1.21	87,094	1.83 2.05	419,931	0.38	195,494	0.81
,086	16,822	1.85	15,140	2.05	42,605	0.73	30,607	1.02
			44.0	4.04	50.4			
11.3	17.5	0.65	11.2	1.01	59.1	0.19	18.0	0.63
864.6	232.9	1.57	165.8	2.20	886.0	0.41	406.6	0.90
0.0	42.6	N/A	14.8	N/A	175.9	N/A	0.0	N/A
					•			0.96
05.0	746.0	1.48	444.5	2.49	2,849.5	0.39	1,185.1	0.93
	40.0		0.5	0.40	44.0	0.00		
								0.65
				-				0.92
								N/A
								0.99
	524 6	ロおとし	3/5/4	1 1/1 1	P.3(1 A	0.79	446.5	0.96
1 2	729.1 105.0 4.4 141.4 0.0 282.8 428.6	105.0     746.0       4.4     12.3       141.4     163.8       0.0     30.0       282.8     318.6	105.0     746.0     1.48       4.4     12.3     0.36       141.4     163.8     0.86       0.0     30.0     N/A       282.8     318.6     0.89	105.0     746.0     1.48     444.5       4.4     12.3     0.36     9.5       141.4     163.8     0.86     140.0       0.0     30.0     N/A     12.5       282.8     318.6     0.89     213.4	105.0     746.0     1.48     444.5     2.49       4.4     12.3     0.36     9.5     0.46       141.4     163.8     0.86     140.0     1.01       0.0     30.0     N/A     12.5     N/A       282.8     318.6     0.89     213.4     1.32	105.0     746.0     1.48     444.5     2.49     2,849.5       4.4     12.3     0.36     9.5     0.46     11.2       141.4     163.8     0.86     140.0     1.01     167.8       0.0     30.0     N/A     12.5     N/A     33.3       282.8     318.6     0.89     213.4     1.32     327.4	105.0     746.0     1.48     444.5     2.49     2,849.5     0.39       4.4     12.3     0.36     9.5     0.46     11.2     0.39       141.4     163.8     0.86     140.0     1.01     167.8     0.84       0.0     30.0     N/A     12.5     N/A     33.3     N/A       282.8     318.6     0.89     213.4     1.32     327.4     0.86	105.0     746.0     1.48     444.5     2.49     2,849.5     0.39     1,185.1       4.4     12.3     0.36     9.5     0.46     11.2     0.39     6.8       141.4     163.8     0.86     140.0     1.01     167.8     0.84     153.2       0.0     30.0     N/A     12.5     N/A     33.3     N/A     0.0

Beds Set Up & Staffed 122 Discharges 6,724 Inpatient Days 28,792 Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

Yes Yes Average Beds Used 0 Discharges 0 Inpatient Days 0

Bassinets 19 823 Total Births Newborn Days 1,056

# **034 SSM Health St Agnes Hospital** Fond du Lac, WI 54935

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	77	4,590	19,184	68.3%	52.6	4.2
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	1	5	64	816	44.7%	2.2	12.8
Hospice	1	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	2	0	0	0	0.0%	0.0	0.0
Pediatric, acute	1	0	0	0	0.0%	0.0	0.0
Obstetrics	1	19	915	2,431	35.1%	6.7	2.7
Psychiatric	2	9	819	3,088	94.0%	8.5	3.8
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	5	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	12	336	3,273	74.7%	9.0	9.7
Step-Down (Special Care)	1	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	7	6	11.3	Surgical Personnel	10	13	18.5
Physicians & Dentists	35	4	37.7	Radiological Services Personnel	13	35	37.5
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	8	4	10.0
Dental Hygienists	0	0	0.0	Occupational Therapists	5	8	9.9
Registered Nurses	118	314	329.4	Occupational Therapy Assistants/Aides	1	2	2.2
Certified Nurse Midwives	0	0	0.0	Physical Therapists	25	10	31.8
Licensed Practical Nurses	3	10	9.6	Physical Therapy Assistants/Aides	2	3	4.7
Ancillary Nursing Personnel	0	0	0.0	Recreational Therapists	0	0	0.0
Physician Assistants	1	0	1.0	Dietitians & Nutritionists	2	3	3.8
Nurse Practitioners	19	4	22.1	Psychologists	9	1	9.7
Certified Registered Nurse Anesthetists	3	1	3.6	Social Workers	2	6	5.9
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals	110	225	241.1
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel	169	160	263.7
Pharmacy Personnel	25	17	37.8				
Clinical Laboratory Personnel	0	0	0.0	Тс	otal 571	841	1,105.0

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

# 034 SSM Health St Agnes Hospital

Fond du Lac, WI 54935			All GMS Ho	spitals	Analysis Are	a	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	3 Value	Ratio	7 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	<b>Gross Patient Revenue</b>									
Medicare	\$502,823,736	54.8%	48.2%	1.14	49.9%	1.10	48.7%	1.13	54.0%	1.01
Medical Assistance	\$94,089,011	10.3%	14.2%	0.72	11.2%	0.91	13.0%	0.79	11.1%	0.92
Commercial	\$295,739,786	32.2%	32.4%	1.00	35.7%	0.90	32.4%	1.00	31.9%	1.01
All Other	\$24,373,011	2.7%	5.2%	0.51	3.1%	0.84	5.9%	0.45	2.9%	0.91
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$387,703,190	42.3%	37.1%	1.14	36.8%	1.15	38.0%	1.11	40.4%	1.05
Medical Assistance	\$86,662,879	9.5%	11.2%	0.84	8.8%	1.07	10.4%	0.91	10.3%	0.91
Commercial	\$130,130,946	14.2%	14.9%	0.95	16.3%	0.87	15.8%	0.90	12.4%	1.15
Charity Care	\$8,864,104	1.0%	0.7%	1.32	0.8%	1.25	0.8%	1.20	0.3%	2.97
Bad Debt	-\$850,965	-0.1%	0.8%	N/A	0.7%	N/A	0.8%	N/A	1.4%	N/A
All Other	\$15,561,157	1.7%	3.1%	0.54	1.8%	0.95	3.4%	0.50	1.7%	0.99
Total Deductions	\$628,071,311	68.5%	67.9%	1.01	65.2%	1.05	69.2%	0.99	66.5%	1.03
Other Revenue & Net Gains of										
Other Revenue as % of Total		2.7%	6.4%	0.42	2.4%	1.10	7.4%	0.36	0.1%	20.11
Net Gains/Losses as % of N	Net Income	47.0%	11.1%	4.25	16.2%	2.90	7.6%	6.21	29.2%	1.61
Expenses as % of Total Expe										
Salary/Fringe Benefits	\$124,656,901	49.2%	41.6%	1.18	38.2%	1.29	40.0%	1.23	30.4%	1.62
Supplies & Services	\$112,805,968	44.5%	52.7%	0.84	56.2%	0.79	54.9%	0.81	57.5%	0.77
Capital Component	\$16,054,564	6.3%	5.7%	1.10	5.6%	1.12	5.1%	1.25	12.0%	0.53
Fiscal Statistics	4									
Operating Margin (%)		14.6%	6.4%	2.30	11.1%	1.32	5.8%	2.51	26.2%	0.56
Total Hospital Net Income (	%)	24.4%	7.1%	3.44	13.0%	1.88	6.3%	3.89	33.4%	0.73
Return on Equity (%)	,	11.2%	3.1%	3.66	9.2%	1.21	4.7%	2.41	13.5%	0.83
Current Ratio		77.1	2.9	26.83	27.3	2.82	5.7	13.57	47.4	1.63
Days in Net Patient Account	ts Receivable	47.3	85.9	0.55	50.2	0.94	57.7	0.82	50.9	0.93
Average Payment Period		9.9	125.5	0.08	13.9	0.71	46.2	0.22	22.4	0.44
Equity Financing (%)		96.0%	57.8%	1.66	94.3%	1.02	72.7%	1.32	76.4%	1.26
Long-Term Debt to Equity R	Ratio	0.0	0.4	N/A	0.0	N/A	0.2	N/A	0.2	N/A
Times Interest Earned		-359,074.6	12.0	N/A	761.1	N/A	12.2	N/A	26.5	N/A
Total Asset Turnover		0.4	0.4	0.95	0.7	0.58	0.7	0.55	0.4	1.11
Average Age of Plant (Years	s)	6.8	19.6	0.35	8.8	0.77	13.4	0.50	4.5	1.50
Increase (Decrease) Total N		-2.4%	3.9%	N/A	5.6%	N/A	3.5%	N/A	0.9%	N/A
Outpatient Gross Revenue		70.0%	67.6%	1.04	71.7%	0.98	62.1%	1.13	71.5%	0.98
Net Revenue Statistics	(10 Juli 19 Ju									
Inpatient Net Revenue per I	Discharge	\$13,347	\$19,469	0.69	\$13,116	1.02	\$22,156	0.60	\$13,870	0.96
Inpatient Net Revenue per I		\$3,175	\$3,859	0.82	\$3,156	1.01	\$4,083	0.78	\$2,974	1.07
Outpatient Net Revenue pe	=	\$1,042	\$875	1.19	\$911	1.14	\$987	1.06	\$1,002	1.04
Income Stat		1	•	sets	¥ -	:	·	-	d Balances	
Gross Patient Revenue (GPR)	\$917,025,544	Cash & Ca	sh Equivalents	3013	\$1,900	Curre	nt Liabilities	tios a r air		5,520,261
Less Deductions	\$628,071,311		t Receivables		\$37,470,636		Term Debt		Ψ	\$0
Net Patient Revenue	\$288,954,233	Other Rece			\$1,140,732		Liabilities		\$22	2,360,818
Plus Other Revenue	\$7,962,505		5.145.00		ψ1,110,702		total			3,881,079
Total Revenue	\$296,916,739	Land Build	lings & Equipmer	nt (Net)	\$204,001,719	Cub			ΨΖΟ	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
Less Expenses	\$253,517,433	Other Asse		(1.101)	\$487,936,186	Unres	tricted Fund Ba	lance	\$701	,670,094
Non-Operating Gains/Losses	\$38,469,928		·- <del>-</del>		Ψ 101,000,100		cted Fund Bala			7,907,851
Net Income	\$81,869,234	Total Asset	s		\$730,551,173		Liabilities & Fun			),551,173
140t III00IIIC	ψ01,000,204	, IUIAI ASSEI			Ψ100,001,110	iolai	LIGDIIIIICS & I UII	u Dalalice	φιου	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

**035 Fort HealthCare** 611 East Sherman Avenue

Fort Atkinson, WI 53538 920-568-5000 Fiscal Year: 10/01 to 09/30

Type:

GMS General Medical & Surgical County: Je Analysis Area: So Volume Group: 6

Jefferson Southern (1)

cal \

Control: Other Not-For-Profit

920-300-3000			Contro	J1. U	unci inot-i or-i id	,,,,,				
			All GMS Ho	spitals	Analysis	Area	Volume G	roup	FY 2023	vs. 2022
					1		6			
Selected Utilization Statistics		FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)										
Adult Medical-Surgical		64.4%	61.5%	1.05	59.9%	1.08	62.5%	1.03	82.3%	0.78
Obstetrics		26.7%	41.1%	0.65	39.5%	0.05	35.5%	0.75	25.8%	1.04
Pediatrics		0.0%	67.0%	N/A	66.9%	N/A	90.3%	N/A	0.0%	N/A
Total Hospital		50.1%	61.6%	0.81	61.8%	0.81	61.3%	0.82	63.8%	0.78
Average Census (Patients)										
Adult Medical-Surgical		9.0	24.9	0.36	26.8	0.34	27.9	0.32	11.5	0.78
Obstetrics		2.1	5.0	0.43	4.5	0.47	4.2	0.51	2.1	1.04
Pediatrics		0.0	1.7	N/A	2.8	N/A	3.6	N/A	0.0	N/A
Total Hospital		12.5	44.9	0.28	55.6	0.23	54.3	0.23	16.0	0.78
Average Length of Stay (Days)										
Adult Medical-Surgical		3.9	4.5	0.85	4.5	0.85	4.4	0.87	4.5	0.85
Obstetrics		2.3	2.4	0.94	2.6	0.89	2.4	0.95	2.4	0.95
Pediatrics		0.0	3.8	N/A	4.6	N/A	3.4	N/A	0.0	N/A
Total Hospital		3.6	4.9	0.74	5.1	0.71	4.7	0.76	4.4	0.82
Surgical Operations										
Inpatient		341	989	0.34	948	0.36	1,120	0.30	355	0.96
Outpatient		4,651	4,208	1.11	4,423	1.05	5,321	0.87	4,041	1.15
Inpatient as % of All Surgeries		6.8%	19.0%	0.36	17.6%	0.39	17.4%	0.39	8.1%	0.85
Outpatient Visits						4.04	004.400			
Non-Emergency Visits		248,835	131,799	1.89	185,542	1.34	201,183	1.24	241,457	1.03
Emergency Visits		17,932	16,822	1.07	18,373	0.98	23,507	0.76	17,285	1.04
Full-Time Equivalents (FTEs)					40.0	0.00	40.4			
Administrators		4.8	17.5	0.28	18.2	0.26 0.66	18.1	0.27	4.8	1.01
Nurses, Licensed		185.0	232.9	0.79	281.6	0.86	312.2	0.59	171.6	1.08
Ancillary Nursing Personnel		14.4	42.6	0.34	39.5	0.36	44.9	0.32	11.7	1.23
All Other Personnel		482.0	453.0	1.06	649.6	0.74	592.5	0.81	459.8	1.05
Total FTEs		686.2	746.0	0.92	989.0	0.09	967.7	0.71	647.8	1.06
FTEs per 100 Patient Census (A	djusted)	2.5	40.0	0.00	44.4	0.31	0.7	0.26	2.0	4.00
Administrators Nurses, Licensed		3.5 133.9	12.3 163.8	0.28 0.82	11.4 176.3	0.31	9.7 167.7	0.36 0.80	3.2 114.1	1.09 1.17
		10.4	30.0	0.62	24.8	0.76	24.1	0.80	7.8	1.17
Ancillary Nursing Personnel All Other Personnel		348.8	318.6	1.09	406.7	0.42	318.3	1.10	305.7	1.3 <del>4</del> 1.14
Total FTEs		496.6	516.6 524.6	0.95	619.1	0.80	510.3 519.9	0.96	430.8	1.14
		Contract with:	J24.U							1.13
Total Hospital:  Beds Set Up & Staffed	25	Health Maintenance			care-certified Soverage Beds Us				rn Nursery: sinets 10	
	25 1,272		ν Yes		verage beds os ischarges	<del>c</del> u	0	Total E		335
	1,272 1,569	Organization (HMO)	)		patient Days		0		orn Days	ააა 615
inpatient Days	+,509	Preferred Provider	Yes	111	patient Days		U	MEMD	oni Days	010

Yes

Organization (PPO)

# 035 Fort HealthCare

Fort Atkinson, WI 53538

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	09/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	14	853	3,293	64.4%	9.0	3.9
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	4	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	1	0	0	0	0.0%	0.0	0.0
Obstetrics	1	8	342	781	26.7%	2.1	2.3
Psychiatric	4	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	4	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	5	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	3	86	495	45.2%	1.4	5.8
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	4	1	4.8	Surgical Personnel		4	3	4.8
Physicians & Dentists	30	6	31.9	Radiological Services Personnel		14	14	23.3
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		1	6	2.7
Dental Hygienists	0	0	0.0	Occupational Therapists		3	5	7.2
Registered Nurses	58	120	143.2	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		11	16	18.7
Licensed Practical Nurses	10	17	19.6	Physical Therapy Assistants/Aides		2	2	3.5
Ancillary Nursing Personnel	10	22	14.4	Recreational Therapists		0	0	0.0
Physician Assistants	4	1	4.9	Dietitians & Nutritionists		1	2	2.3
Nurse Practitioners	11	6	14.2	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	5	7	8.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		58	71	84.3
Health Info Mgmt-Administrators/Technicians	18	5	20.7	All Other Personnel		164	139	229.8
Pharmacy Personnel	5	8	8.8					
Clinical Laboratory Personnel	8	4	10.1		Total	440	468	686.2

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 035 Fort HealthCare

035 Fort HealthCare				1	İ		Ī	·	-	
Fort Atkinson, WI 53538			All GMS Ho	spitals	Analysis Are	a	Volume G	roup	FY 2023 vs. 2022	
Selected Financial Statistics		FY 2023	Value	Ratio	1 Value	Ratio	6 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$193,071,285	44.4%	48.2%	0.92	43.0%	1.03	44.9%	0.99	43.9%	1.01
Medical Assistance	\$53,697,082	12.3%	14.2%	0.87	12.2%	1.02	18.0%	0.69	12.5%	0.98
Commercial	\$176,265,580	40.5%	32.4%	1.25	35.7%	1.14	32.5%	1.25	41.0%	0.99
All Other	\$11,912,896	2.7%	5.2%	0.52	9.2%	0.30	4.6%	0.60	2.5%	1.11
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$157,201,210	36.1%	37.1%	0.97	33.3%	1.09	35.8%	1.01	35.0%	1.03
Medical Assistance	\$42,296,502	9.7%	11.2%	0.87	9.7%	1.00	14.0%	0.69	9.4%	1.04
Commercial	\$91,709,296	21.1%	14.9%	1.41	17.9%	1.18	13.9%	1.52	20.5%	1.03
Charity Care	\$1,925,803	0.4%	0.7%	0.61	0.6%	0.71	0.5%	0.83	0.4%	1.08
Bad Debt	\$2,013,148	0.5%	0.8%	0.55	0.9%	0.50	0.8%	0.56	1.0%	0.48
All Other	\$8,479,895	1.9%	3.1%	0.62	5.1%	0.38	2.9%	0.68	1.6%	1.20
Total Deductions	\$303,625,854	69.8%	67.9%	1.03	67.5%	1.03	67.9%	1.03	67.9%	1.03
Other Revenue & Net Gains o										
Other Revenue as % of Total		10.0%	6.4%	1.57	3.6%	2.77	6.1%	1.65	12.7%	0.79
Net Gains/Losses as % of N		93.2%	11.1%	8.42	53.3%	1.75	10.0%	9.33	127.4%	0.73
Expenses as % of Total Expen				<del></del>						
Salary/Fringe Benefits	\$79,420,609	54.8%	41.6%	1.32	45.0%	1.22	43.9%	1.25	51.1%	1.07
Supplies & Services	\$53,954,581	37.3%	52.7%	0.71	48.7%	0.77	49.1%	0.76	40.1%	0.93
Capital Component	\$11,458,801	7.9%	5.7%	1.38	6.4%	1.24	6.9%	1.14	8.8%	0.90
Fiscal Statistics	Ψ11,400,0011			!		!:47	0.970	!:!7		0.30
Operating Margin (%)		0.8%	6.4%	0.12	3.7%	0.20	7.1%	0.11	3.1%	0.24
Total Hospital Net Income (9	%)	10.1%	7.1%	1.43	7.7%	1.32	7.1%	1.29	-13.4%	N/A
Return on Equity (%)	70)	6.6%	3.1%	2.15	3.8%	1.73	2.1%	3.14	-6.7%	N/A
Current Ratio		2.0	2.9	0.68	3.0	0.65	2.170	0.89	2.4	0.80
Days in Net Patient Account	e Possivable	52.9	85.9	0.62	65.9	0.80	2.2 119.9	0.69	53.7	0.80
	s Neceivable	52.9 53.7	125.5	0.02	98.2	0.55	229.7	0.44	46.5	1.16
Average Payment Period		76.9%			50.5%	1.52				1.10
Equity Financing (%)	_+i-		57.8%	1.33			53.3%	1.44	72.1%	
Long-Term Debt to Equity R	allo	0.2	0.4	0.49	0.4	0.46	0.5	0.40	0.3	0.66
Times Interest Earned		11.4	12.0	0.95	9.1	1.25	9.1	1.26	-9.7	N/A
Total Asset Turnover	`	0.6	0.4	1.38	0.5	1.24	0.3	2.21	0.6	1.01
Average Age of Plant (Years		18.2	19.6	0.93	15.8	1.15	25.3	0.72	15.8	1.16
Increase (Decrease) Total N		6.5%	3.9%	1.65	7.9%	0.82	4.1%	1.59	3.6%	1.80
Outpatient Gross Revenue (	% of lotal GPR)	91.4%	67.6%	1.35	64.7%	1.41	71.5%	1.28	89.0%	1.03
Net Revenue Statistics	S	A7.554	040 400	0.00	004.704	0.05	040.000	0.44	00.040	4.00
Inpatient Net Revenue per D		\$7,554	\$19,469	0.39	\$21,761	0.35	\$18,306	0.41	\$6,913	1.09
Inpatient Net Revenue per D		\$2,212	\$3,859	0.57	\$4,214	0.52	\$3,976	0.56	\$1,532	1.44
Outpatient Net Revenue per	Visit	\$464	\$875	0.53	\$819	0.57	\$752	0.62	\$455	1.02
Income State		1		ssets		1	Liabili	ities & Fun	d Balances	
Gross Patient Revenue (GPR)	\$434,946,843		sh Equivalents		\$10,755,080	Curre	nt Liabilities		\$20	0,395,021
Less Deductions	\$303,625,854	Net Patien	t Receivables		\$19,022,052	Eong-	Term Debt		\$36	6,835,620
Net Patient Revenue	\$131,320,989	: Other Rece	eivables		\$4,318,150	Other	Liabilities			\$0
Plus Other Revenue	\$14,626,574					Sub	total		\$57	7,230,641
Total Revenue	\$145,947,562	Land, Build	dings & Equipmer	nt (Net)	\$49,465,199	:				
Less Expenses	\$144,833,991	Other Asse	ets		\$163,968,550	Unres	stricted Fund Ba	alance	\$190	0,298,390
Non-Operating Gains/Losses	\$15,201,656	:				Restr	icted Fund Bala	nce		\$0
Net Income	\$16,315,227	Total Asset	ts		\$247,529,031	Total	Liabilities & Fur	nd Balance	\$247	7,529,031

### 311 Ascension SE Wisconsin Hospital - Franklin Campus

10101 S. 27th Street Franklin, WI 53132 414

Fiscal Year: Type:

07/01 to 06/30 GMS

County: Analysis Area: General Medical & Surgical

Milwaukee Milwaukee County (2B)

Volume Group:

4-325-4700	Control:	Religious Organization

		All GMS Ho	ospitals	Analysis Area 2B		Volume Group 3		FY 2023 vs	s. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	101.4%	61.5%	1.65	76.0%	1.33	32.8%	3.09	112.0%	0.91
Obstetrics	0.0%	41.1%	N/A	50.2%	N/A	18.9%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	92.5%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	108.6%	61.6%	1.76	76.0%	1.43	35.7%	3.05	137.8%	0.79
Average Census (Patients)									
Adult Medical-Surgical	15.2	24.9	0.61	84.6	0.18	5.6	2.72	17.9	0.85
Obstetrics	0.0	5.0	N/A	19.6	N/A	8.0	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	9.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	35.8	44.9	0.80	130.7	0.27	8.1	4.45	44.1	0.81
Average Length of Stay (Days)									
Adult Medical-Surgical	4.7	4.5	1.04	5.4	0.87	3.8	1.24	5.2	0.92
Obstetrics	0.0	2.4	N/A	2.6	N/A	2.1	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	3.4	N/A	0.0	N/A	0.0	N/A
Total Hospital	5.0	4.9	1.04	6.0	0.84	3.8	1.32	5.7	0.89
Surgical Operations									
Inpatient	443	989	0.45	2,630	0.17	135	3.29	514	0.86
Outpatient	1,187	4,208	0.28	5,126	0.23	1,616	0.73	1,208	0.98
Inpatient as % of All Surgeries	27.2%	19.0%	1.43	33.9%	0.80	7.7%	3.53	29.8%	0.91
Outpatient Visits									
Non-Emergency Visits	59,027	131,799	0.45	218,170	0.27	55,406	1.07	72,985	0.81
Emergency Visits	19,748	16,822	1.17	34,394	0.57	8,784	2.25	21,170	0.93
Full-Time Equivalents (FTEs)					0.40				
Administrators	8.0	17.5	0.46	42.7	0.19	10.8	0.74	11.0	0.73
Nurses, Licensed	103.0	232.9	0.44	550.7	0.19	65.3	1.58	107.4	0.96
Ancillary Nursing Personnel	20.4	42.6	0.48	120.2	0.17	8.4	2.41	19.5	1.04
All Other Personnel	122.1	453.0	0.27	947.6	0.13	151.7	0.80	131.9	0.93
Total FTEs	253.5	746.0	0.34	1,661.2	0.15	236.3	1.07	269.8	0.94
FTEs per 100 Patient Census (Adjusted)					0.55	a	0.07		
Administrators	7.9	12.3	0.64	14.4	0.55	21.5	0.37	9.5	0.84
Nurses, Licensed	102.0	163.8	0.62	185.1	0.55	129.7	0.79	92.3	1.11
Ancillary Nursing Personnel	20.2	30.0	0.67	40.4	0.50	16.8	1.20	16.8	1.20
All Other Personnel	121.0	318.6	0.38	318.5	0.38	301.4	0.40	113.5	1.07
Total FTEs	251.1	524.6	0.48	558.3	0.45	469.3	0.54	232.1	1.08
Total Hospital:	Contract with:			care-certified S				Nursery:	
Beds Set Up & Staffed 33	Health Maintenance	е ,,	Α	verage Beds Use	ed	0	Bassi	nets	0

33
2,599
13,078

Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

Yes

Yes

Average Beds Used Discharges Inpatient Days

Bassinets 0 **Total Births** 0 0 Newborn Days 0

# 311 Ascension SE Wisconsin Hospital - Franklin Campus

Franklin, WI 53132

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	15	1,176	5,553	101.4%	15.2	4.7
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	3	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	3	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	3	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	18	1,421	7,525	114.5%	20.6	5.3
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		N	umber	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Fu	II-Time	Part-Time	FTE
Administrators/Assistant Administrators	8	0	8.0	Surgical Personnel		8	4	8.0
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		22	21	30.8
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		10	4	11.3
Dental Hygienists	0	0	0.0	Occupational Therapists		4	6	4.5
Registered Nurses	82	47	102.0	Occupational Therapy Assistants/Aides		0	1	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		4	5	5.3
Licensed Practical Nurses	1	0	1.0	Physical Therapy Assistants/Aides		0	1	0.0
Ancillary Nursing Personnel	11	36	20.4	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		3	4	4.1
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		18	11	19.5
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		17	10	21.6
Pharmacy Personnel	10	10	13.2					
Clinical Laboratory Personnel	0	0	0.0		Total	199	165	253.5

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 311 Ascension SE Wisconsin Hospital - Franklin Campus

ranklin, WI 53132			All GMS Ho	spitals		Analysis Area		Volume Group		FY 2023 vs. 2022	
Selected Financial Statistics		FY 2023	Value	Ratio	2B Value	Ratio	3 Value	Ratio	FY 2022	Ratio	
Gross Revenue as % of Total	Gross Patient Revenue										
Medicare	\$162,568,160	54.0%	48.2%	1.12	47.5%	1.14	50.4%	1.07	53.7%	1.01	
Medical Assistance	\$39,235,691	13.0%	14.2%	0.92	20.6%	0.63	11.9%	1.09	11.4%	1.15	
Commercial	\$93,235,151	31.0%	32.4%	0.96	29.1%	1.06	34.9%	0.89	33.1%	0.9	
All Other	\$5,785,324	1.9%	5.2%	0.37	2.7%	0.70	2.7%	0.70	1.9%	1.0	
<b>Deductions as % of Total Gro</b>	ss Patient Revenue										
Medicare	\$125,402,906	41.7%	37.1%	1.12	38.0%	1.10	34.8%	1.20	41.3%	1.0	
Medical Assistance	\$34,580,774	11.5%	11.2%	1.03	16.0%	0.72	8.4%	1.37	10.1%	1.1	
Commercial	\$40,622,726	13.5%	14.9%	0.91	14.2%	0.95	13.4%	1.01	15.1%	0.8	
Charity Care	\$3,392,850	1.1%	0.7%	1.55	1.0%	1.19	0.7%	1.63	1.2%	0.9	
Bad Debt	\$4,104,873	1.4%	0.8%	1.61	0.8%	1.79	1.0%	1.42	1.6%	0.8	
All Other	\$2,126,943	0.7%	3.1%	0.23	1.4%	0.50	1.9%	0.38	0.6%	1.1	
Total Deductions	\$210,231,072	69.9%	67.9%	1.03	71.4%	0.98	60.1%	1.16	70.0%	1.0	
Other Revenue & Net Gains of											
Other Revenue as % of Total		0.6%	6.4%	0.09	9.2%	0.07	3.7%	0.16	0.8%	0.8	
Net Gains/Losses as % of N		N/A	11.1%	N/A	N/A	N/A	21.8%	N/A	N/A	N/A	
Expenses as % of Total Expe						: ?/:	<del></del>				
Salary/Fringe Benefits	\$30,450,529	35.4%	41.6%	0.85	33.3%	1.06	46.1%	0.77	37.5%	0.9	
Supplies & Services	\$50,226,924	58.4%	52.7%	1.11	61.4%	0.95	46.6%	1.25	56.0%	1.0	
Capital Component	\$5,303,254;	6.2%	5.7%	1.07	5.3%	1.17	7.3%	0.85	6.5%	0.9	
Fiscal Statistics						! : ! !					
Operating Margin (%)		5.7%	6.4%	0.89	9.2%	0.62	8.5%	0.66	5.8%	0.9	
Total Hospital Net Income (%)		5.5%	7.1%	0.78	5.8%	0.96	10.7%	0.52	5.7%	0.9	
Return on Equity (%)		5.1%	3.1%	1.66	4.0%	1.26	2.9%	1.77	5.2%	0.9	
Current Ratio		4.8	2.9	1.67	13.4	0.36	1.7	2.79	4.6	1.0	
Days in Net Patient Account	ts Receivable	50.2	85.9	0.58	55.9	0.90	136.5	0.37	50.8	0.9	
Average Payment Period	3 Receivable	23.6	125.5	0.19	25.4	0.93	286.0	0.08	24.7	0.9	
Equity Financing (%)		85.3%	57.8%	1.48	88.1%	0.97	49.5%	1.72	85.1%	1.0	
Long-Term Debt to Equity R	atio	0.0	0.4	N/A	0.1	N/A	0.6	N/A	0.0	N/.	
Times Interest Earned	allo	0.0	12.0	N/A	9.8	N/A	15.7	N/A	0.0	N/	
Total Asset Turnover		0.9	0.4	2.15	0.7	1.28	0.3	3.49	0.0	1.0	
Average Age of Plant (Years	-1	9.3	19.6	0.47	13.4	0.69	26.1	0.36	7.5	1.0	
		-4.7%	3.9%	N/A	2.3%	N/A	9.7%	0.30 N/A	-3.6%	1.3	
Increase (Decrease) Total N		-4.7 % 64.7%			56.1%	1.15	84.3%		62.0%	1.0	
Outpatient Gross Revenue ( Net Revenue Statistics	(% or lotal GFK)	04.7 70	67.6%	0.96	30.170	1.19	04.370	0.77	02.070	1.0	
	Discharge	¢12 220	¢10.460	0.60	¢27.420	0.48	¢14 000	0.89	¢12.000	0.9	
Inpatient Net Revenue per I		\$13,238 \$2,644	\$19,469	0.68 0.69	\$27,430		\$14,823		\$13,998		
Inpatient Net Revenue per I Outpatient Net Revenue per			\$3,859		\$4,579	0.58	\$3,524	0.75	\$2,464	1.0	
•		\$765	\$875	0.87	\$907	0.84	\$832	0.92	\$639	1.2	
Income Statement			As		Liabilities & Fund						
Gross Patient Revenue (GPR)	\$300,824,325		sh Equivalents		\$168,784		nt Liabilities		\$5	5,275,22	
ess Deductions	\$210,231,072		Receivables		\$12,456,915		Long-Term Debt		<u>.</u> .	\$	
Net Patient Revenue	\$90,593,253	Other Rece	eivables		\$348,826	Other Liabilities			9,248,35		
Plus Other Revenue	\$552,078				<b>4-</b>	Sub	total	\$14	1,523,57		
Total Revenue	\$91,145,330		lings & Equipmer	nt (Net)	\$72,765,005	:					
ess Expenses	\$85,980,706	Other Asse	ets		\$13,289,182		stricted Fund Ba	\$84	1,505,13		
1 0	-\$125,000					· Restri	icted Fund Bala	nce		\$	
lon-Operating Gains/Losses  Net Income	\$5,039,623	Total Asset			\$99,028,712		Liabilities & Fur			9,028,71	

# 313 Midwest Orthopedic Specialty Hospital

10101 South 27th Street Franklin, WI 53132 414-817-5800

Inpatient Days

1,221

Preferred Provider

Organization (PPO)

Fiscal Year: 01/01 to 12/31 Type:

GMS

General Medical & Surgical

County: Analysis Area: Milwaukee Milwaukee County (2B)

Volume Group: 2

		All GMS Hospitals Analysis Area 2B		Area	Volume G 2	roup	FY 2023 vs. 2022		
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	0.0%	61.5%	N/A	76.0%	N/A	19.5%	N/A	0.0%	N/A
Obstetrics	0.0%	41.1%	N/A	50.2%	N/A	12.6%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	92.5%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	20.9%	61.6%	0.34	76.0%	0.27	19.6%	1.06	25.4%	0.82
Average Census (Patients)									
Adult Medical-Surgical	0.0	24.9	N/A	84.6	N/A	2.6	N/A	0.0	N/A
Obstetrics	0.0	5.0	N/A	19.6	N/A	0.5	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	9.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	3.3	44.9	0.07	130.7	0.03	2.9	1.16	4.1	0.82
Average Length of Stay (Days)									
Adult Medical-Surgical	0.0	4.5	N/A	5.4	N/A	3.6	N/A	0.0	N/A
Obstetrics	0.0	2.4	N/A	2.6	N/A	1.8	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	3.4	N/A	0.0	N/A	0.0	N/A
Total Hospital	2.2	4.9	0.45	6.0	0.36	3.2	0.67	2.2	0.97
Surgical Operations									
Inpatient	585	989	0.59	2,630	0.22	169	3.45	679	0.86
Outpatient	4,624	4,208	1.10	5,126	0.90	1,744	2.65	4,526	1.02
Inpatient as % of All Surgeries	11.2%	19.0%	0.59	33.9%	0.33	8.9%	1.27	13.0%	0.86
Outpatient Visits									
Non-Emergency Visits	68,801	131,799	0.52	218,170	0.32	28,500	2.41	8,347	8.24
Emergency Visits	0	16,822	N/A	34,394	N/A	5,439	N/A	0	N/A
Full-Time Equivalents (FTEs)									
Administrators	9.1	17.5	0.52	42.7	0.21	5.9	1.54	5.7	1.59
Nurses, Licensed	60.4	232.9	0.26	550.7	0.11	39.4	1.53	57.6	1.05
Ancillary Nursing Personnel	14.9	42.6	0.35	120.2	0.12	6.0	2.49	14.3	1.04
All Other Personnel	69.2	453.0	0.15	947.6	0.07	78.1	0.89	44.2	1.57
Total FTEs	153.6	746.0	0.21	1,661.2	0.09	129.4	1.19	121.7	1.26
FTEs per 100 Patient Census (Adjusted)									
Administrators	43.2	12.3	3.52	14.4	3.01	29.9	1.45	26.5	1.63
Nurses, Licensed	288.2	163.8	1.76	185.1	1.56	199.9	1.44	268.4	1.07
Ancillary Nursing Personnel	71.1	30.0	2.37	40.4	1.76	30.4	2.34	66.5	1.07
All Other Personnel	330.6	318.6	1.04	318.5	1.04	396.6	0.83	206.1	1.60
Total FTEs	733.1	524.6	1.40	558.3	1.31	656.8	1.12	567.4	1.29
Total Hospital:	Contract with:			care-certified Sv			Newborn		
Beds Set Up & Staffed 16	Health Maintenance	Yes		verage Beds Use	∍d	0	Bassir		0
Discharges 561	Organization (HMO)	162	D	scharges		0	Total E		0

Yes

Inpatient Days

0

Newborn Days

0

# **313 Midwest Orthopedic Specialty Hospital** Franklin, WI 53132

		Beds Set Up				Average	Average	
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay	
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)	
General Medical-Surgical								
Adult Medical-Surgical, Acute	3	0	0	0	0.0%	0.0	0.0	
Orthopedic	1	16	561	1,221	20.9%	3.3	2.2	
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0	
Hospice	3	0	0	0	0.0%	0.0	0.0	
Acute Long-Term Care	4	0	0	0	0.0%	0.0	0.0	
Other Acute	3	0	0	0	0.0%	0.0	0.0	
Pediatric, acute	3	0	0	0	0.0%	0.0	0.0	
Obstetrics	3	0	0	0	0.0%	0.0	0.0	
Psychiatric	3	0	0	0	0.0%	0.0	0.0	
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0	
ICU/CCU								
Medical-Surgical Intensive Care	3	0	0	0	0.0%	0.0	0.0	
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0	
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0	
Burn Care	3	0	0	0	0.0%	0.0	0.0	
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0	
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0	
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0	
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0	
Subacute care	5	0	0	0	0.0%	0.0	0.0	
Other inpatient	3_	0	0	0	0.0%	0.0	0.0	

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	8	2	9.1	Surgical Personnel		21	1	21.8
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		2	0	2.0
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		0	0	0.0
Dental Hygienists	0	0	0.0	Occupational Therapists		0	0	0.0
Registered Nurses	44	26	60.2	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		0	1	0.0
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		0	0	0.0
Ancillary Nursing Personnel	13	18	14.9	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	1	0.2	All Other Health Professionals		34	7	34.7
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		6	4	7.9
Pharmacy Personnel	0	0	0.0					
Clinical Laboratory Personnel	0	0	0.0		Total	129	64	153.6

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

# 313 Midwest Orthopedic Specialty Hospital

Franklin, WI 53132			All GMS Hospitals		Analysis Are	a	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	2B Value	Ratio	2 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$104,393,845	43.5%	48.2%	0.90	47.5%	0.92	47.8%	0.91	42.9%	1.02
Medical Assistance	\$14,858,923	6.2%	14.2%	0.44	20.6%	0.30	12.9%	0.48	6.8%	0.92
Commercial	\$118,967,501	49.6%	32.4%	1.53	29.1%	1.70	35.2%	1.41	50.1%	0.99
All Other	\$1,615,040	0.7%	5.2%	0.13	2.7%	0.25	4.2%	0.16	0.3%	2.44
Deductions as % of Total Gro	oss Patient Revenue									
Medicare	\$81,541,917	34.0%	37.1%	0.92	38.0%	0.89	28.9%	1.18	31.8%	1.07
Medical Assistance	\$13,444,635	5.6%	11.2%	0.50	16.0%	0.35	8.0%	0.70	5.8%	0.96
Commercial	\$54,509,098	22.7%	14.9%	1.52	14.2%	1.60	13.7%	1.66	22.7%	1.00
Charity Care	\$420,871	0.2%	0.7%	0.24	1.0%	0.18	0.6%	0.31	0.3%	0.60
Bad Debt	\$2,346,318	1.0%	0.8%	1.15	0.8%	1.28	0.8%	1.19	1.0%	0.94
All Other	\$380,308	0.2%	3.1%	0.05	1.4%	0.11	5.2%	0.03	0.0%	4.21
Total Deductions	\$152,643,146	63.6%	67.9%	0.94	71.4%	0.89	57.3%	1.11	61.7%	1.03
Other Revenue & Net Gains of	or Losses									
Other Revenue as % of Total		0.7%	6.4%	0.12	9.2%	0.08	2.9%	0.25	0.7%	1.04
Net Gains/Losses as % of N	Net Income	1.0%	11.1%	0.09	N/A	N/A	7.9%	0.13	0.3%	3.77
Expenses as % of Total Expe	enses									
Salary/Fringe Benefits	\$18,103,266	32.7%	41.6%	0.79	33.3%	0.98	41.9%	0.78	27.3%	1.20
Supplies & Services	\$35,000,919	63.3%	52.7%	1.20	61.4%	1.03	51.7%	1.22	69.2%	0.91
Capital Component	\$2,214,511	4.0%	5.7%	0.70	5.3%	0.76	6.4%	0.62	3.5%	1.13
Fiscal Statistics										
Operating Margin (%)		37.0%	6.4%	5.82	9.2%	4.03	12.9%	2.87	37.5%	0.99
Total Hospital Net Income (	%)	37.3%	7.1%	5.25	5.8%	6.44	13.9%	2.69	37.5%	0.99
Return on Equity (%)		63.5%	3.1%	20.75	4.0%	15.76	1.2%	54.19	57.8%	1.10
Current Ratio		4.0	2.9	1.39	13.4	0.30	1.0	4.03	3.2	1.27
Days in Net Patient Accoun	ts Receivable	59.5	85.9	0.69	55.9	1.07	442.3	0.13	67.6	0.88
Average Payment Period		55.7	125.5	0.44	25.4	2.19	1183.6	0.05	80.9	0.69
Equity Financing (%)		76.8%	57.8%	1.33	88.1%	0.87	33.2%	2.31	75.9%	1.01
Long-Term Debt to Equity F	Ratio	0.0	0.4	N/A	0.1	N/A	1.2	N/A	0.0	N/A
Times Interest Earned		0.0	12.0	N/A	9.8	N/A	46.5	N/A	0.0	N/A
Total Asset Turnover		1.7	0.4	3.97	0.7	2.35	0.1	20.30	1.5	1.10
Average Age of Plant (Year	s)	14.4	19.6	0.74	13.4	1.07	99.6	0.14	14.7	0.98
Increase (Decrease) Total N	Net Patient Revenue	11.2%	3.9%	2.84	2.3%	4.86	20.1%	0.56	9.6%	1.16
Outpatient Gross Revenue	(% of Total GPR)	84.0%	67.6%	1.24	56.1%	1.50	85.5%	0.98	80.2%	1.05
Net Revenue Statistics										
Inpatient Net Revenue per I	Discharge	\$28,946	\$19,469	1.49	\$27,430	1.06	\$16,973	1.71	\$24,493	1.18
Inpatient Net Revenue per I	Day	\$13,300	\$3,859	3.45	\$4,579	2.90	\$3,576	3.72	\$10,441	1.27
Outpatient Net Revenue pe	r Visit	\$1,065	\$875	1.22	\$907	1.18	\$948	1.12	\$7,708	0.14
Income Statement			As	sets		: '	Liabili	d Balances		
Gross Patient Revenue (GPR)	\$239,835,308	Cash & Ca	sh Equivalents		\$16,584,972	Curre	nt Liabilities		\$8	3,203,711
Less Deductions	\$152,643,146		t Receivables		\$14,216,169	Long-Term Debt			\$0	
Net Patient Revenue	\$87,192,162	Other Rece			\$585,817	Other Liabilities			\$3	3,792,271
Plus Other Revenue	\$650,746		51145100				Subtotal			1,995,982
Total Revenue	\$87,842,908	Land, Build	lings & Equipmer	nt (Net)	\$18,887,426	:				
Less Expenses	\$55,318,696	Other Asse		. ,	\$1,487,883	Unres	stricted Fund Ba	lance	\$39	9,766,285
Non-Operating Gains/Losses	\$331,338				, .	Restricted Fund Balance			,	\$0
Net Income	\$32,855,550	Total Asset	s		\$51,762,267		Liabilities & Fun		\$51	1,762,267
	, , , , , , , , , , ,				, , , , , , , , , , , , , , , , , , , ,				7-	, - ,

# 037 Gundersen Moundview Hospital and Clinics

402 W Lake Street, PO Box 40

Friendship, WI 53934

608-339-3331

Fiscal Year: Type:

Control:

10/01 to 09/30

GMS Critical Access Hospital Other Not-For-Profit County: Analysis Area: Adams

ysis Area: North Central (6)

Volume Group: 2

			All GMS Hospitals A		Analysis	Analysis Area		roup	FY 2023 vs. 2022	
					6		2			
Selected Utilization Statistics		FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)										
Adult Medical-Surgical		5.6%	61.5%	0.09	56.9%	0.10	19.5%	0.29	4.1%	1.35
Obstetrics		0.0%	41.1%	N/A	33.7%	N/A	12.6%	N/A	0.0%	N/A
Pediatrics		0.0%	67.0%	N/A	64.1%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital		5.6%	61.6%	0.09	51.1%	0.11	19.6%	0.28	4.1%	1.35
Average Census (Patients)										
Adult Medical-Surgical		1.4	24.9	0.06	14.9	0.09	2.6	0.54	1.0	1.35
Obstetrics		0.0	5.0	N/A	3.0	N/A	0.5	N/A	0.0	N/A
Pediatrics		0.0	1.7	N/A	2.6	N/A	0.0	N/A	0.0	N/A
Total Hospital		1.4	44.9	0.03	28.6	0.05	2.9	0.48	1.0	1.35
Average Length of Stay (Days	)									
Adult Medical-Surgical	•	3.9	4.5	0.85	4.7	0.83	3.6	1.07	3.6	1.08
Obstetrics		0.0	2.4	N/A	2.4	N/A	1.8	N/A	0.0	N/A
Pediatrics		0.0	3.8	N/A	4.1	N/A	0.0	N/A	0.0	N/A
Total Hospital		3.9	4.9	0.80	4.1	0.94	3.2	1.21	3.5	1.10
Surgical Operations										
Inpatient		0	989	N/A	1,050	N/A	169	N/A	0	N/A
Outpatient		224	4,208	0.05	4,075	0.05	1,744	0.13	140	1.60
Inpatient as % of All Surgerie	s	0.0%	19.0%	N/A	20.5%	N/A	8.9%	N/A	0.0%	N/A
Outpatient Visits										
Non-Emergency Visits		20,781	131,799	0.16	89,194	0.23	28,500	0.73	29,298	0.71
Emergency Visits		6,000	16,822	0.36	12,167	0.49	5,439	1.10	5,756	1.04
Full-Time Equivalents (FTEs)										
Administrators		0.0	17.5	N/A	21.2	N/A	5.9	N/A	0.0	N/A
Nurses, Licensed		33.8	232.9	0.15	219.5	0.15	39.4	0.86	22.1	1.53
Ancillary Nursing Personnel		1.0	42.6	0.02	62.9	0.02	6.0	0.17	2.2	0.46
All Other Personnel		84.3	453.0	0.19	424.5	0.20	78.1	1.08	90.4	0.93
Total FTEs		119.1	746.0	0.16	728.1	0.16	129.4	0.92	114.6	1.04
FTEs per 100 Patient Census (	Adjusted)									
Administrators		0.0	12.3	N/A	16.3	N/A	29.9	N/A	0.0	N/A
Nurses, Licensed		589.0	163.8	3.60	168.3	3.50	199.9	2.95	111.5	5.28
Ancillary Nursing Personnel		17.4	30.0	0.58	48.2	0.36	30.4	0.57	11.0	1.59
All Other Personnel		1,468.5	318.6	4.61	325.5	4.51	396.6	3.70	457.0	3.21
Total FTEs		2,075.0	524.6	3.96	558.3	3.72	656.8	3.16	579.5	3.58
Total Hospital:		Contract with:			care-certified S			Newborn	Nursery:	
Beds Set Up & Staffed	25	Health Maintenance	e .,	Average Beds Us			4	Bassir	Bassinets	
Discharges	130	Organization (HM	Voo		Discharges		56	Total B	Births	0
Inpatient Days	507	Preferred Provider		Ir	patient Days		1,032	Newb	orn Days	0
		i iololica i lovidci	- No							

No

Organization (PPO)

# 037 Gundersen Moundview Hospital and Clinics

Friendship, WI 53934

•		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	09/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	25	131	507	5.6%	1.4	3.9
Orthopedic	5	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	5	0	0	0	0.0%	0.0	0.0
Hospice	5	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	5	0	0	0	0.0%	0.0	0.0
Obstetrics	5	0	0	0	0.0%	0.0	0.0
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	5	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Numbe	r Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Tim	e Part-Time	FTE
Administrators/Assistant Administrators	0	0	0.0	Surgical Personnel	0	1	0.7
Physicians & Dentists	1	0	1.0	Radiological Services Personnel	3	0	3.0
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	1	1	1.3
Dental Hygienists	0	0	0.0	Occupational Therapists	1	2	1.6
Registered Nurses	27	2	27.8	Occupational Therapy Assistants/Aides	0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists	3	2	4.6
Licensed Practical Nurses	1	0	1.0	Physical Therapy Assistants/Aides	4	0	4.0
Ancillary Nursing Personnel	1	0	1.0	Recreational Therapists	0	0	0.0
Physician Assistants	2	0	2.0	Dietitians & Nutritionists	0	0	0.0
Nurse Practitioners	3	0	3.0	Psychologists	0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers	1	0	1.0
Clinical Nurse Specialists	2	0	2.0	All Other Health Professionals	9	4	10.8
Health Info Mgmt-Administrators/Technicians	1	0	1.0	All Other Personnel	33	4	34.9
Pharmacy Personnel	7	5	9.4				
Clinical Laboratory Personnel	3	0	3.0		Total 109	21	119.1

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 037 Gundersen Moundview Hospital and Clinics

Selected Financial Statistics	<b>037 Gundersen Moundview Hos</b> Friendship, WI 53934			All GMS Ho	spitals	Analysis Are	a	Volume Group		FY 2023 vs	s. 2022
Medical Assistance   \$25,605,948    43,2%   48,2%   0.90   51,9%   0.83   47,8%   0.90   29,3%   Medical Assistance   \$10,712,610    18,1%   14,2%   1.27   13,6%   0.71   53,2%   0.58   34,9%   0.71   53,2%   0.58   34,9%   0.71   53,2%   0.58   34,9%   0.76   14,9%   0.70	Selected Financial Statistics		FY 2023	Value	Ratio	6 Value	Ratio	2 Value	Ratio	FY 2022	Ratio
Medical Assistance	Gross Revenue as % of Total	Gross Patient Revenue									
Commercial   \$12,141,885  20.5%   32.4%   0.63   28.8%   0.71   35.2%   0.58   34.9%   0.80   All Other   \$10.004,564   16.2%   5.2%   3.49   5.7%   3.19   4.2%   0.78   17.8%   17	Medicare	\$25,605,948	43.2%	48.2%	0.90	51.9%	0.83	47.8%	0.90	29.3%	1.47
All Other   \$10,804,564    18,2%   5,2%   3,49   5,7%   3,19   4,2%   4,33   17,8%	Medical Assistance	\$10,712,610	18.1%	14.2%	1.27	13.6%	1.33	12.9%	1.40	18.0%	1.01
All Other   \$10,804,564    18,2%   5,2%   3,49   5,7%   3,19   4,2%   4,33   17,8%	Commercial	\$12,141,858	20.5%	32.4%	0.63	28.8%	0.71	35.2%	0.58	34.9%	0.59
Medical Assistance	All Other	\$10,804,564	18.2%	5.2%	3.49	5.7%	3.19	4.2%	4.33	17.8%	1.02
Medical Assistance   \$5,440,093   9.2%   11.2%   0.82   10.8%   0.85   8.0%   1.14   16.1%   Commercial   \$6168,966   10.4%   14.9%   0.70   10.2%   1.02   13.7%   0.76   10.8%   Charity Care   \$875,701   1.5%   0.7%   2.02   0.5%   3.07   0.6%   2.61   0.6%   Charity Care   \$875,701   1.5%   0.7%   2.02   0.5%   3.07   0.6%   2.61   0.6%   Charity Care   \$875,701   1.5%   0.7%   0.08   0.7%   0.08   0.8%   0.06   0.7%   0.08   0.8%   0.06   0.3%   0.06   0.7%   0.08   0.8%   0.06   0.3%   0.06   0.7%   0.08   0.8%   0.06   0.3%   0.06   0.7%   0.08   0.8%   0.06   0.2%   0.20   1.2%   0.06   0.2%   0.28   0.28   0.29   0.	Deductions as % of Total Gro	ss Patient Revenue									
Commercial   \$6,165,896   10,4%   14,9%   0,70   10,2%   1,02   13,7%   0,76   10,8%   Charity Care   \$875,701   1,5%   0,7%   2,02   0,5%   3,07   0,6%   2,61   0,6%   Bad Debt   \$29,884   0,1%   0,8%   0,06   0,3%   0,06   0,3%   All Other   \$608,165   1,0%   3,1%   0,33   3,7%   0,28   5,2%   0,20   1,2%   Commercial   0,5%   0,66   0,5%   0,69   5,73%   0,77   43,9%   0,06   0,06   0,07%   0,06   0,09   0,06   0,07%   0,06   0,09   0,06   0,07%   0,06   0,09   0,06   0,07%   0,06   0,09   0,07%   0,06   0,09   0,07%   0,06   0,09   0,07%   0,06   0,09   0,07%   0,09   0,07%   0,09   0,07%   0,09   0,07%   0,09   0,07%   0,09   0,09   0,07%   0,09   0,07%   0,09   0,09   0,07%   0,09   0,09   0,07%   0,09   0,09   0,07%   0,09   0,09   0,07%   0,09	Medicare	\$13,003,250	21.9%	37.1%	0.59	38.3%	0.57	28.9%	0.76	14.9%	1.47
Commercial   \$6,165,866  10.4%   14.9%   0.70   10.2%   1.02   13.7%   0.76   10.8%   Charity Care   \$875,701   1.5%   0.7%   2.02   0.5%   3.07   0.6%   2.61   0.6%   Bad Debt   \$29,884   0.1%   0.8%   0.06   0.7%   0.08   0.08   0.06   0.3%   All Other   \$608,165   1.0%   3.1%   0.33   3.7%   0.28   5.2%   0.20   1.2%   0.26   0.6%	Medical Assistance	\$5,440,093	9.2%	11.2%	0.82	10.8%	0.85	8.0%	1.14	16.1%	0.57
Bad Debt	Commercial	\$6,165,896	10.4%	14.9%		10.2%	1.02	13.7%	0.76	10.8%	0.96
Bad Debt	Charity Care										2.47
All Other											0.16
Total Deductions   \$26,122,989;   44.1%   67.9%   0.65   64.1%   0.69   57.3%   0.77   43.9%											0.87
Other Revenue as % of Total Revenue         0.9%         6.4%         0.13         3.3%         0.26         2.9%         0.29         2.8%           Other Revenue as % of Total Revenue         39.9%         11.1%         3.61         43.0%         0.93         7.9%         5.07         12.2%           Expenses as % of Total Expenses         SalaryFringe Benefits         \$11,221,627;         34.7%         41.6%         0.84         38.8%         0.89         41.9%         0.83         33.4%           Supplies & Services         \$20,498,415;         63.4%         52.7%         1.20         56.2%         1.13         51.7%         1.23         64.0%           Supplies & Services         \$20,498,415;         63.4%         52.7%         1.20         56.2%         1.13         51.7%         1.23         64.0%           Supplies & Services         \$20,498,415;         63.4%         52.7%         1.20         56.2%         1.13         51.7%         1.23         64.0%           Capital Component         \$591,873;         1.8%         5.7%         0.32         4.9%         0.37         6.4%         0.29         2.6%           Fiscal Statistics           Operating Margin (%)         3.3%         6.4% <td< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>1.00</td></td<>											1.00
Cher Revenue as % of Total Revenue   0.9%   6.4%   0.13   3.3%   0.26   2.9%   0.29   2.8%   Net Gains/Losses as % of Net Income   39.9%   11.1%   3.61   43.0%   0.93   7.9%   5.07   12.2%											
Net Gains/Losses as % of Net Income   39.9%   11.1%   3.61   43.0%   0.93   7.9%   5.07   12.2%			0.9%	6.4%	0.13	3.3%	0.26	2.9%	0.29	2.8%	0.30
Salary Fringe Benefits	_										3.27
Salary/Fringe Benefits   \$11,221,627   34.7%   41.6%   0.84   38.8%   0.89   41.9%   0.83   33.4%     Supplies & Services   \$20,498,415   63.4%   52.7%   1.20   56.2%   1.13   51.7%   1.23   64.0%     Capital Component   \$591,873   1.8%   5.7%   0.32   4.9%   0.37   6.4%   0.29   2.6%     Fiscal Statistics											
Supplies & Services   \$20,498,415   63.4%   52.7%   1.20   56.2%   1.13   51.7%   1.23   64.0%   Capital Component   \$591,873   1.8%   5.7%   0.32   4.9%   0.37   6.4%   0.29   2.6%			34.7%	41.6%	0.84	38.8%	0.89	41.9%	0.83	33.4%	1.04
Capital Component   \$591,873   1.8%   5.7%   0.32   4.9%   0.37   6.4%   0.29   2.6%											0.99
Fiscal Statistics											0.71
Operating Margin (%)   3.3%   6.4%   0.52   1.4%   2.34   12.9%   0.26   2.6%	· · · · · · · · · · · · · · · · · · ·										
Total Hospital Net Income (%)   5.4%   7.1%   0.77   2.5%   2.19   13.9%   0.39   3.0%   Return on Equity (%)   8.4%   3.1%   2.74   0.6%   15.12   1.2%   7.16   4.3%   2.74   0.5%   1.0   6.59   1.0   6.92   8.4   0.20   1.0   1.0   0.0			3.3%	6.4%	0.52	1.4%	2.34	12.9%	0.26	2.6%	1.27
Return on Equity (%)         8.4%         3.1%         2.74         0.6%         15.12         1.2%         7.16         4.3%           Current Ratio         6.9         2.9         2.40         1.0         6.59         1.0         6.92         8.4           Days in Net Patient Accounts Receivable         33.5         85.9         0.39         174.2         0.19         442.3         0.08         27.1           Average Payment Period         23.8         125.5         0.19         378.0         0.06         1183.6         0.02         19.1           Equity Financing (%)         89.9%         57.8%         1.56         34.7%         2.59         33.2%         2.70         91.8%           Long-Term Debt to Equity Ratio         0.0         0.4         0.02         1.1         0.01         1.2         0.01         0.0           Times Interest Earned         290.4         12.0         24.13         5.7         50.98         46.5         6.24         399.3           Total Asset Turnover         1.5         0.4         3.53         0.2         6.82         0.1         18.04         1.4           Average Age of Plant (Years)         7.0         19.6         0.36         39.8		6)									1.83
Current Ratio         6.9         2.9         2.40         1.0         6.59         1.0         6.92         8.4           Days in Net Patient Accounts Receivable         33.5         85.9         0.39         174.2         0.19         442.3         0.08         27.1           Average Payment Period         23.8         125.5         0.19         378.0         0.06         1183.6         0.02         19.1           Equity Financing (%)         89.9%         57.8%         1.56         34.7%         2.59         33.2%         2.70         91.8%           Long-Term Debt to Equity Ratio         0.0         0.4         0.02         1.1         0.01         1.2         0.01         0.0           Times Interest Earned         290.4         12.0         24.13         5.7         50.98         46.5         6.24         399.3           Total Asset Turnover         1.5         0.4         3.53         0.2         6.82         0.1         18.04         1.4           Average Age of Plant (Years)         7.0         19.6         0.36         39.8         0.18         99.6         0.07         5.1           Increase (Decrease) Total Net Patient Revenue         17.1%         3.9%         4.33 <t< td=""><td></td><td>·,</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>1.94</td></t<>		·,									1.94
Days in Net Patient Accounts Receivable   33.5   85.9   0.39   174.2   0.19   442.3   0.08   27.1											0.82
Average Payment Period       23.8       125.5       0.19       378.0       0.06       1183.6       0.02       19.1         Equity Financing (%)       89.9%       57.8%       1.56       34.7%       2.59       33.2%       2.70       91.8%         Long-Term Debt to Equity Ratio       0.0       0.4       0.02       1.1       0.01       1.2       0.01       0.0         Times Interest Earned       290.4       12.0       24.13       5.7       50.98       46.5       6.24       399.3         Total Asset Turnover       1.5       0.4       3.53       0.2       6.82       0.1       18.04       1.4         Average Age of Plant (Years)       7.0       19.6       0.36       39.8       0.18       99.6       0.07       5.1         Increase (Decrease) Total Net Patient Revenue       17.1%       3.9%       4.33       3.0%       5.65       20.1%       0.85       32.3%         Outpatient Gross Revenue (% of Total GPR)       93.8%       67.6%       1.39       73.4%       1.28       85.5%       1.10       94.8%         Net Revenue Statistics         Inpatient Net Revenue per Discharge       \$9,109       \$19,469       0.47       \$16,243       0.56		s Receivable									1.23
Equity Financing (%) 89.9% 57.8% 1.56 34.7% 2.59 33.2% 2.70 91.8% Long-Term Debt to Equity Ratio 0.0 0.4 0.02 1.1 0.01 1.2 0.01 0.0 Times Interest Earned 290.4 12.0 24.13 5.7 50.98 46.5 6.24 399.3 Total Asset Turnover 1.5 0.4 3.53 0.2 6.82 0.1 18.04 1.4 Average Age of Plant (Years) 7.0 19.6 0.36 39.8 0.18 99.6 0.07 5.1 Increase (Decrease) Total Net Patient Revenue 17.1% 3.9% 4.33 3.0% 5.65 20.1% 0.85 32.3% Outpatient Gross Revenue (% of Total GPR) 93.8% 67.6% 1.39 73.4% 1.28 85.5% 1.10 94.8% Net Revenue Statistics Inpatient Net Revenue per Discharge \$9,109 \$19.469 0.47 \$16,243 0.56 \$16,973 0.54 \$7,618 Inpatient Net Revenue per Day \$9,109 \$3,859 2.36 \$3,215 2.83 \$3,576 2.55 \$1,009 Outpatient Net Revenue per Visit \$1,173 \$875 1.34 \$1,234 0.95 \$948 1.24 \$780 Septient Revenue (GPR) \$59,264,981 Cash & Cash & Cash Equivalents Septient Revenue (GPR) \$59,264,981 Cash & Cash Equivalents Septient Revenue (GPR) \$59,264,981 Cash & Cash Equivalents Septient Revenue (GPR) \$59,264,981 Cash & Cash Equivalents Septient Revenue (GPR) \$59,264,981 Cash & Cash Equivalents Septient Revenue (GPR) \$59,264,981 Cash & Cash Equivalents Septient Revenue (GPR) \$59,264,981 Cash & Cash Equivalents Septient Revenue (GPR) \$59,264,981 Cash & Cash Equivalents Septient Revenue (GPR) \$59,264,981 Cash & Cash Equivalents Septient Revenue (GPR) \$59,264,981 Cash & Cash Equivalents Septient Revenue (GPR) \$59,264,981 Cash & Cash Equivalents Septient Revenue (GPR) \$59,264,981 Cash & Cash & Cash Equivalents Septient Revenue (GPR) \$59,264,981 Cash & Cash & Cash Equivalents Septient Revenue (GPR) \$59,264,981 Cash & Cash Equivalents Septient Revenue (GPR) \$59,264,981 Cash & Cash & Cash Equivalents Septient Revenue (GPR) \$59,264,981 Cash & Cash & Cash Equivalents Septient Revenue (GPR) \$59,264,981 Cash & Cash & Cash Equivalents Septient Revenue (GPR) \$59,264,981 Cash & Cash & Cash Equivalents Septient Revenue (GPR) \$59,264,981 Cash & Cash & Cash & Cash & Cash & Cash & Cash & Cash & Cash & Cash & Cash & Cash & Cash & Cash & Cash & Cash & Cash & Cash & Cash & C		5 1 (555) Valsio									1.25
Long-Term Debt to Équity Ratio 0.0 0.4 0.02 1.1 0.01 1.2 0.01 0.0 Times Interest Earned 290.4 12.0 24.13 5.7 50.98 46.5 6.24 399.3 Total Asset Turnover 1.5 0.4 3.53 0.2 6.82 0.1 18.04 1.4 Average Age of Plant (Years) 7.0 19.6 0.36 39.8 0.18 99.6 0.07 5.1 Increase (Decrease) Total Net Patient Revenue 17.1% 3.9% 4.33 3.0% 5.65 20.1% 0.85 32.3% Outpatient Gross Revenue (% of Total GPR) 93.8% 67.6% 1.39 73.4% 1.28 85.5% 1.10 94.8% Net Revenue Statistics Inpatient Net Revenue per Discharge Sp.109 \$19,469 0.47 \$16,243 0.56 \$16,973 0.54 \$7,618 Inpatient Net Revenue per Day \$9,109 \$3,859 2.36 \$3,215 2.83 \$3,576 2.55 \$1,009 Outpatient Net Revenue per Visit \$1,173 \$875 1.34 \$1,234 0.95 \$948 1.24 \$780 Income Statement Gross Patient Revenue (GPR) \$59,264,981 Cash & Cash & Cash Equivalents Sp.109 Cash & Cash & Cash Equivalents Sp.109 Cash & Cash Equivalents Sp.109 Cash & Cash Equivalents Sp.109 Cash & Cash Equivalents Sp.109 Cash											0.98
Times Interest Earned 290.4 12.0 24.13 5.7 50.98 46.5 6.24 399.3 Total Asset Turnover 1.5 0.4 3.53 0.2 6.82 0.1 18.04 1.4 Average Age of Plant (Years) 7.0 19.6 0.36 39.8 0.18 99.6 0.07 5.1 Increase (Decrease) Total Net Patient Revenue 17.1% 3.9% 4.33 3.0% 5.65 20.1% 0.85 32.3% Outpatient Gross Revenue (% of Total GPR) 93.8% 67.6% 1.39 73.4% 1.28 85.5% 1.10 94.8% Net Revenue Statistics Inpatient Net Revenue per Discharge \$9,109 \$19,469 0.47 \$16,243 0.56 \$16,973 0.54 \$7,618 Inpatient Net Revenue per Day \$9,109 \$3,859 2.36 \$3,215 2.83 \$3,576 2.55 \$1,009 Outpatient Net Revenue per Visit \$1,173 \$875 1.34 \$1,234 0.95 \$948 1.24 \$780 Income Statement Gross Patient Revenue (GPR) \$59,264,981 Cash & Cash Equivalents Sees Seductions \$26,122,989 Net Patient Receivables \$10,815,233 Current Liabilities \$2, Net Patient Revenue \$33,141,992 Other Receivables \$91,926 Other Liabilities		atio									0.80
Total Asset Turnover 1.5 0.4 3.53 0.2 6.82 0.1 18.04 1.4 Average Age of Plant (Years) 7.0 19.6 0.36 39.8 0.18 99.6 0.07 5.1 Increase (Decrease) Total Net Patient Revenue 17.1% 3.9% 4.33 3.0% 5.65 20.1% 0.85 32.3% Outpatient Gross Revenue (% of Total GPR) 93.8% 67.6% 1.39 73.4% 1.28 85.5% 1.10 94.8%  Net Revenue Statistics Inpatient Net Revenue per Discharge \$9,109 \$19,469 0.47 \$16,243 0.56 \$16,973 0.54 \$7,618 Inpatient Net Revenue per Day \$9,109 \$3,859 2.36 \$3,215 2.83 \$3,576 2.55 \$1,009 Outpatient Net Revenue per Visit \$1,173 \$875 1.34 \$1,234 0.95 \$948 1.24 \$780  Income Statement  Gross Patient Revenue (GPR) \$59,264,981 Cash & Cash & Equivalents Net Revenue (GPR) \$26,122,989 Net Patient Receivables Net Patient Revenue \$33,141,992 Other Receivables \$91,926 Other Liabilities  Total Assets Service 1.4 1.4 1.4 1.4 1.4 1.4 1.4 1.4 1.4 1.4											0.73
Average Age of Plant (Years) 7.0 19.6 0.36 39.8 0.18 99.6 0.07 5.1 Increase (Decrease) Total Net Patient Revenue 17.1% 3.9% 4.33 3.0% 5.65 20.1% 0.85 32.3% Outpatient Gross Revenue (% of Total GPR) 93.8% 67.6% 1.39 73.4% 1.28 85.5% 1.10 94.8% Net Revenue Statistics  Inpatient Net Revenue per Discharge 19,109 \$19,469 0.47 \$16,243 0.56 \$16,973 0.54 \$7,618 Inpatient Net Revenue per Day 9,109 \$3,859 2.36 \$3,215 2.83 \$3,576 2.55 \$1,009 Outpatient Net Revenue per Visit \$1,173 \$875 1.34 \$1,234 0.95 \$948 1.24 \$780 Income Statement  Gross Patient Revenue (GPR) \$59,264,981 Cash & Cash Equivalents Net Patient Revenue \$33,141,992 Other Receivables \$91,926 Other Liabilities \$91,926 Other Liabilities											1.04
Increase (Decrease) Total Net Patient Revenue		)		_							1.37
Outpatient Gross Revenue (% of Total GPR)         93.8%         67.6%         1.39         73.4%         1.28         85.5%         1.10         94.8%           Net Revenue Statistics         Inpatient Net Revenue per Discharge         \$9,109         \$19,469         0.47         \$16,243         0.56         \$16,973         0.54         \$7,618           Inpatient Net Revenue per Day         \$9,109         \$3,859         2.36         \$3,215         2.83         \$3,576         2.55         \$1,009           Outpatient Net Revenue per Visit         \$1,173         \$875         1.34         \$1,234         0.95         \$948         1.24         \$780           Assets         Liabilities & Fund Balances           Gross Patient Revenue (GPR)         \$59,264,981         Cash & Cash Equivalents         \$10,815,233         Current Liabilities         \$2,           Less Deductions         \$26,122,989         Net Patient Receivables         \$3,039,278         Long-Term Debt         \$           Net Patient Revenue         \$33,141,992         Other Receivables         \$91,926         Other Liabilities											0.53
Net Revenue Statistics           Inpatient Net Revenue per Discharge         \$9,109         \$19,469         0.47         \$16,243         0.56         \$16,973         0.54         \$7,618           Inpatient Net Revenue per Day         \$9,109         \$3,859         2.36         \$3,215         2.83         \$3,576         2.55         \$1,009           Outpatient Net Revenue per Visit         \$1,173         \$875         1.34         \$1,234         0.95         \$948         1.24         \$780           Income Statement           Gross Patient Revenue (GPR)         \$59,264,981         Cash & Cash Equivalents         \$10,815,233         Current Liabilities         \$2,           Less Deductions         \$26,122,989         Net Patient Receivables         \$3,039,278         Long-Term Debt         \$           Net Patient Revenue         \$33,141,992         Other Receivables         \$91,926         Other Liabilities											0.99
Inpatient Net Revenue per Discharge		70 OI 10tal OI 10		07.070	1.99	7.5.7.70	1.20	09.970		97.070	0.99
Inpatient Net Revenue per Day Outpatient Net Revenue per Visit \$1,173 \$875 \$1.34 \$1,234 \$0.95 \$9.48 \$1.24 \$780 \$1.009 \$1.000000000000000000000000000000000000		)ischarge	\$Q 10Q	\$10.460	0.47	\$16 2 <b>/</b> 3	0.56	\$16 Q73	0.54	<b>\$7.618</b>	1.20
Outpatient Net Revenue per Visit         \$1,173         \$875         1.34         \$1,234         0.95         \$948         1.24         \$780           Income Statement           Gross Patient Revenue (GPR)         \$59,264,981         Cash & Cash Equivalents         \$10,815,233         Current Liabilities         \$2,000           Less Deductions         \$26,122,989         Net Patient Receivables         \$3,039,278         Long-Term Debt         \$30,000           Net Patient Revenue         \$33,141,992         Other Receivables         \$91,926         Other Liabilities			' '	' '							9.03
Income StatementAssetsLiabilities & Fund BalancesGross Patient Revenue (GPR)\$59,264,981Cash & Cash Equivalents\$10,815,233Current Liabilities\$2,Less Deductions\$26,122,989Net Patient Receivables\$3,039,278Long-Term Debt\$Net Patient Revenue\$33,141,992Other Receivables\$91,926Other Liabilities											1.50
Gross Patient Revenue (GPR) \$59,264,981 Cash & Cash Equivalents \$10,815,233 Current Liabilities \$2, Less Deductions \$26,122,989 Net Patient Receivables \$3,039,278 Long-Term Debt \$ Net Patient Revenue \$33,141,992 Other Receivables \$91,926 Other Liabilities			ψ1,173 :		-	Ψ1,204	:				1.50
Less Deductions \$26,122,989 Net Patient Receivables \$3,039,278 Long-Term Debt \$ Net Patient Revenue \$33,141,992 Other Receivables \$91,926 Other Liabilities			C 0 C-		sets	<b>#40 045 000</b>			ties & Fun		070 400
Net Patient Revenue \$33,141,992 Other Receivables \$91,926 Other Liabilities	,			•							2,073,498
							. •			;	\$168,787
Plus Other Revenue \$286,029 \$2.									0.0	\$0	
,,									\$2	2,242,285	
							•			<b>*</b> 4 <b>*</b>	000 011
			Other Assets			\$2,822,654				\$19,922,214	
			·			400 101 ===	Restricted Fund Balance			\$538,369	
Net Income \$1,858,547 Total Assets \$22,164,500 Total Liabilities & Fund Balance \$22,	Net Income	\$1,858,547	i lotal Asset	S		\$22,164,500	otal	Liabilities & Fun	d Balance	\$22	2,164,500

# 195 Orthopaedic Hospital of Wisconsin

1,588

Organization (PPO)

Yes

Preferred Provider

475 West River Woods Parkway

Glendale, WI 53212 414-961-6800

Inpatient Days

Fiscal Year: 01/01 to 12/31

Partnership

Inpatient Days

Type: GMS

Control:

General Medical & Surgical

County: Milwaukee Analysis Area:

Milwaukee County (2B)

Volume Group:

0

Newborn Days

0

		All GMS Ho	ospitals	Analysis 2B	Area	Volume G 2	roup	FY 2023 vs	s. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	0.0%	61.5%	N/A	76.0%	N/A	19.5%	N/A	0.0%	N/A
Obstetrics	0.0%	41.1%	N/A	50.2%	N/A	12.6%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	92.5%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	14.5%	61.6%	0.24	76.0%	0.19	19.6%	0.74	19.6%	0.74
Average Census (Patients)									
Adult Medical-Surgical	0.0	24.9	N/A	84.6	N/A	2.6	N/A	0.0	N/A
Obstetrics	0.0	5.0	N/A	19.6	N/A	0.5	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	9.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	4.4	44.9	0.10	130.7	0.03	2.9	1.51	5.9	0.74
Average Length of Stay (Days)									
Adult Medical-Surgical	0.0	4.5	N/A	5.4	N/A	3.6	N/A	0.0	N/A
Obstetrics	0.0	2.4	N/A	2.6	N/A	1.8	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	3.4	N/A	0.0	N/A	0.0	N/A
Total Hospital	1.6	4.9	0.34	6.0	0.27	3.2	0.51	1.9	0.88
Surgical Operations									
Inpatient	936	989	0.95	2,630	0.36	169	5.53	1,158	0.81
Outpatient	7,982	4,208	1.90	5,126	1.56	1,744	4.58	7,662	1.04
Inpatient as % of All Surgeries	10.5%	19.0%	0.55	33.9%	0.31	8.9%	1.19	13.1%	0.80
Outpatient Visits									
Non-Emergency Visits	64,572	131,799	0.49	218,170	0.30	28,500	2.27	57,750	1.12
Emergency Visits	0	16,822	N/A	34,394	N/A	5,439	N/A	0	N/A
Full-Time Equivalents (FTEs)									
Administrators	8.0	17.5	0.46	42.7	0.19	5.9	1.36	8.0	1.00
Nurses, Licensed	71.6	232.9	0.31	550.7	0.13	39.4	1.82	67.6	1.06
Ancillary Nursing Personnel	0.7	42.6	0.02	120.2	0.01	6.0	0.11	0.6	1.05
All Other Personnel	145.5	453.0	0.32	947.6	0.15	78.1	1.86	153.4	0.95
Total FTEs	225.8	746.0	0.30	1,661.2	0.14	129.4	1.74	229.6	0.98
FTEs per 100 Patient Census (Adjusted)					0.00		4 70		
Administrators	51.7	12.3	4.21	14.4	3.60	29.9	1.73	48.4	1.07
Nurses, Licensed	463.2	163.8	2.83	185.1	2.50	199.9	2.32	409.3	1.13
Ancillary Nursing Personnel	4.4	30.0	0.15	40.4	0.11	30.4	0.14	3.9	1.12
All Other Personnel	940.6	318.6	2.95	318.5	2.95	396.6	2.37	928.5	1.01
Total FTEs	1,459.8	524.6	2.78	558.3	2.61	656.8	2.22	1,390.1	1.05
Total Hospital:	Contract with:		Medicare-certified Swing Beds					Nursery:	_
Beds Set Up & Staffed 30	Health Maintenance	Yes	Average Beds Used			0 Bassinets 0 Total Births			0
Discharges 969	Organization (HMO)	103		ischarges		0		Births	0

# 195 Orthopaedic Hospital of Wisconsin

Glendale, WI 53212

	Level of	Beds Set Up & Staffed	Discharges &	Patient Days	Occupancy	Average Census	Average Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical					, ,	,	· · ·
Adult Medical-Surgical, Acute	3	0	0	0	0.0%	0.0	0.0
Orthopedic	1	30	969	1,588	14.5%	4.4	1.6
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	3	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	3	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	3	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0
Burn Care	3	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	e Part-Time	FTE
Administrators/Assistant Administrators	8	1	8.0	Surgical Personnel	30	3	30.6
Physicians & Dentists	0	0	0.0	Radiological Services Personnel	6	4	6.5
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	0	0	0.0
Dental Hygienists	0	0	0.0	Occupational Therapists	0	5	2.5
Registered Nurses	52	58	71.1	Occupational Therapy Assistants/Aides	0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists	25	15	28.8
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides	4	0	4.0
Ancillary Nursing Personnel	0	1	0.7	Recreational Therapists	0	0	0.0
Physician Assistants	1	0	1.0	Dietitians & Nutritionists	0	1	0.3
Nurse Practitioners	0	1	0.5	Psychologists	0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers	0	3	0.7
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals	18	25	20.3
Health Info Mgmt-Administrators/Technicians	3	0	3.0	All Other Personnel	35	8	39.1
Pharmacy Personnel	4	0	4.0				
Clinical Laboratory Personnel	2	1	2.5		Total 189	128	225.8

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

# 195 Orthopaedic Hospital of Wisconsin

Glendale, WI 53212			All GMS Ho	spitals	Analysis Area		Volume Group		FY 2023 vs. 2022	
Selected Financial Statistics		FY 2023	Value	Ratio	2B Value	Ratio	2 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total (	Gross Patient Revenue									
Medicare	\$117,677,575	47.8%	48.2%	0.99	47.5%	1.01	47.8%	1.00	45.8%	1.05
Medical Assistance	\$15,389,451	6.3%	14.2%	0.44	20.6%	0.30	12.9%	0.49	7.0%	0.89
Commercial	\$112,051,197	45.6%	32.4%	1.41	29.1%	1.56	35.2%	1.30	46.8%	0.97
All Other	\$858,829	0.3%	5.2%	0.07	2.7%	0.13	4.2%	0.08	0.4%	0.85
Deductions as % of Total Gros	s Patient Revenue									
Medicare	\$93,665,921	38.1%	37.1%	1.03	38.0%	1.00	28.9%	1.32	36.3%	1.05
Medical Assistance	\$13,760,450	5.6%	11.2%	0.50	16.0%	0.35	8.0%	0.70	6.2%	0.91
Commercial	\$50,160,924	20.4%	14.9%	1.37	14.2%	1.43	13.7%	1.49	21.1%	0.97
Charity Care	\$113,190	0.0%	0.7%	0.06	1.0%	0.05	0.6%	0.08	0.1%	0.68
Bad Debt	\$893,550	0.4%	0.8%	0.43	0.8%	0.48	0.8%	0.44	0.4%	0.86
All Other	\$134,329	0.1%	3.1%	0.02	1.4%	0.04	5.2%	0.01	0.2%	0.30
Total Deductions	\$158,728,364	64.5%	67.9%	0.95	71.4%	0.90	57.3%	1.13	64.3%	1.00
Other Revenue & Net Gains or	Losses									
Other Revenue as % of Total	Revenue	0.8%	6.4%	0.12	9.2%	0.09	2.9%	0.27	1.8%	0.43
Net Gains/Losses as % of Ne	et Income	0.7%	11.1%	0.06	N/A	N/A	7.9%	0.09	N/A	N/A
Expenses as % of Total Expen	ses									
Salary/Fringe Benefits	\$24,798,847	43.4%	41.6%	1.04	33.3%	1.30	41.9%	1.04	42.6%	1.02
Supplies & Services	\$28,810,430	50.4%	52.7%	0.96	61.4%	0.82	51.7%	0.98	50.0%	1.01
Capital Component	\$3,524,754	6.2%	5.7%	1.07	5.3%	1.17	6.4%	0.96	7.4%	0.83
Fiscal Statistics										
Operating Margin (%)		35.0%	6.4%	5.50	9.2%	3.81	12.9%	2.71	34.6%	1.01
Total Hospital Net Income (%	o)	35.2%	7.1%	4.95	5.8%	6.08	13.9%	2.54	34.6%	1.02
Return on Equity (%)	,	39.8%	3.1%	13.00	4.0%	9.88	1.2%	33.95	38.4%	1.04
Current Ratio		7.1	2.9	2.48	13.4	0.53	1.0	7.18	6.3	1.13
Days in Net Patient Accounts	Receivable	79.9	85.9	0.93	55.9	1.43	442.3	0.18	86.1	0.93
Average Payment Period		41.6	125.5	0.33	25.4	1.64	1183.6	0.04	45.8	0.91
Equity Financing (%)		83.2%	57.8%	1.44	88.1%	0.94	33.2%	2.50	80.6%	1.03
Long-Term Debt to Equity Ra	tio	0.0	0.4	0.06	0.1	0.38	1.2	0.02	0.1	0.36
Times Interest Earned		285.5	12.0	23.73	9.8	29.28	46.5	6.14	344.8	0.83
Total Asset Turnover		1.1	0.4	2.64	0.7	1.56	0.1	13.48	1.1	1.02
Average Age of Plant (Years)	)	10.3	19.6	0.53	13.4	0.77	99.6	0.10	8.3	1.23
Increase (Decrease) Total Ne		10.2%	3.9%	2.59	2.3%	4.43	20.1%	0.51	2.0%	5.08
Outpatient Gross Revenue (%		72.5%	67.6%	1.07	56.1%	1.29	85.5%	0.85	64.9%	1.12
Net Revenue Statistics										
Inpatient Net Revenue per Di	scharge	\$20,047	\$19,469	1.03	\$27,430	0.73	\$16,973	1.18	\$20,946	0.96
Inpatient Net Revenue per Da		\$12,516	\$3,859	3.24	\$4,579	2.73	\$3,576	3.50	\$11,474	1.09
Outpatient Net Revenue per		\$1,064	\$875	1.22	\$907	1.17	\$948	1.12	\$967	1.10
Income State	ment		As	ssets	·	:	Liabili	ities & Fund	d Balances	
Gross Patient Revenue (GPR)	\$245,977,050	Cash & Ca	sh Equivalents		\$22,266,727	Curre	nt Liabilities			5,219,398
Less Deductions	\$158,728,364		Receivables		\$19,100,533		Term Debt			1,469,137
Net Patient Revenue	\$87,248,686	Other Rece			\$0	, .	Liabilities			5,437,508
Plus Other Revenue	\$695,269				,,,	Subtotal				3,126,043
Total Revenue	\$87,943,957				\$30,039,360				<b>410</b>	, 5,5 10
Less Expenses	\$57,134,031				\$6,612,012 Unrestricted Fund Balance			\$64	1,892,589	
LESS EXPENSES		The state of the s				Restricted Fund Balance				,, 0
Non-Operating Gains/Losses	\$214,910				, -, - , -	Restri	icted Fund Bala	nce		\$0

### 315 Aurora Medical Center - Grafton

975 Port Washington Road Grafton, WI 53024

262-392-4321

Fiscal Year: 01/01 to 12/31

Control:

Type: GMS

General Medical & Surgical

Other Not-For-Profit

Analysis Area:

County:

Ozaukee Southeastern (2A)

Volume Group:

202-032-4021			Odrition. Other iv				The state of the s				
			All GMS Ho	spitals	Analysis	Area	Volume G	roup	FY 2023 vs. 2022		
				·	2A		6	.			
Selected Utilization Statistics		FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 202	2 Ratio	
Occupancy Rate (%)										_	
Adult Medical-Surgical		70.9%	61.5%	1.15	63.8%	1.11	62.5%	1.13	90.5%	6 0.78	
Obstetrics		42.0%	41.1%	1.02	44.7%	0.17	35.5%	1.18	43.5%	6 0.97	
Pediatrics		0.0%	67.0%	N/A	0.0%	N/A	90.3%	N/A	0.0%	6 N/A	
Total Hospital		61.3%	61.6%	0.99	63.4%	0.97	61.3%	1.00	63.29	6 0.97	
Average Census (Patients)											
Adult Medical-Surgical		49.6	24.9	1.99	22.9	2.17	27.9	1.78	50.		
Obstetrics		7.6	5.0	1.51	5.1	1.49	4.2	1.80	7.8		
Pediatrics		0.0	1.7	N/A	0.0	N/A	3.6	N/A	0.0		
Total Hospital		80.9	44.9	1.80	42.7	1.89	54.3	1.49	83.4	4 0.97	
Average Length of Stay (Days)											
Adult Medical-Surgical		4.8	4.5	1.05	4.3	1.10	4.4	1.07	5.3	3 0.90	
Obstetrics		2.6	2.4	1.08	2.3	1.12	2.4	1.08	2.	5 1.04	
Pediatrics		0.0	3.8	N/A	0.0	N/A	3.4	N/A	0.0	N/A	
Total Hospital		4.1	4.9	0.84	4.5	0.92	4.7	0.87	4.	5 0.91	
Surgical Operations											
Inpatient		2,053	989	2.08	1,038	1.98	1,120	1.83	1,97	7 1.04	
Outpatient		7,732	4,208	1.84	4,019	1.92	5,321	1.45	7,143		
Inpatient as % of All Surgeries		21.0%	19.0%	1.10	20.5%	1.02	17.4%	1.21	21.79	6 0.97	
Outpatient Visits											
Non-Emergency Visits		141,947	131,799	1.08	117,094	1.21	201,183	0.71	129,71		
Emergency Visits		23,942	16,822	1.42	18,746	1.28	23,507	1.02	22,289	9 1.07	
Full-Time Equivalents (FTEs)											
Administrators		13.0	17.5	0.74	14.2	0.92	18.1	0.72	12.0		
Nurses, Licensed		504.2	232.9	2.17	188.0	2.68	312.2	1.61	449.8		
Ancillary Nursing Personnel		110.6	42.6	2.60	37.4	2.96	44.9	2.47	93.8		
All Other Personnel		700.5	453.0	1.55	333.2	2.10	592.5	1.18	691.		
Total FTEs		1,328.3	746.0	1.78	572.8	2.32	967.7	1.37	1,247.2	2 1.07	
FTEs per 100 Patient Census (A	djusted)										
Administrators		5.2	12.3	0.42	10.1	0.52	9.7	0.54	4.		
Nurses, Licensed		202.5	163.8	1.24	134.3	1.51	167.7	1.21	169.3		
Ancillary Nursing Personnel		44.4	30.0	1.48	26.7	1.66	24.1	1.84	35.3		
All Other Personnel		281.3	318.6	0.88	238.0	1.18	318.3	0.88	260.4		
Total FTEs		533.5	524.6	1.02	409.2	1.30	519.9	1.03	469.0	6 1.14	
Total Hospital:		Contract with:		Medicare-certified Swing Beds					n Nursery:		
Beds Set Up & Staffed	132	Health Maintenance	Yes	Average Beds Used		ed	0	Bassinets		18	
	7,216	Organization (HMO)	) 162		ischarges		0	Total E		1,023	
Inpatient Days 29	9,524	Preferred Provider		In	patient Days		0	Newb	orn Days	3,223	
		0 : " (DDO)	Yes								

Yes

Organization (PPO)

### 315 Aurora Medical Center - Grafton

Grafton, WI 53024

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	70	3,811	18,111	70.9%	49.6	4.8
Orthopedic	1	16	597	2,738	46.9%	7.5	4.6
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	4	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	18	1,058	2,760	42.0%	7.6	2.6
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency		0		0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	2	17	728	4,552	73.4%	12.5	6.3
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	1	11	112	1,363	33.9%	3.7	12.2
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	13	0	13.0	Surgical Personnel	49	10	53.1
Physicians & Dentists	84	18	90.0	Radiological Services Personnel	66	45	87.3
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	12	9	14.7
Dental Hygienists	0	0	0.0	Occupational Therapists	7	14	12.7
Registered Nurses	332	221	452.9	Occupational Therapy Assistants/Aides	0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists	15	16	23.9
Licensed Practical Nurses	3	1	3.0	Physical Therapy Assistants/Aides	4	9	4.0
Ancillary Nursing Personnel	63	127	110.6	Recreational Therapists	0	0	0.0
Physician Assistants	27	2	27.0	Dietitians & Nutritionists	3	2	4.4
Nurse Practitioners	29	7	33.5	Psychologists	1	0	1.0
Certified Registered Nurse Anesthetists	1	0	1.0	Social Workers	8	2	9.5
Clinical Nurse Specialists	13	2	13.8	All Other Health Professionals	61	33	67.1
Health Info Mgmt-Administrators/Technicians	10	4	11.8	All Other Personnel	166	80	190.6
Pharmacy Personnel	32	12	33.7				
Clinical Laboratory Personnel	28	17	34.5		Total 1,055	641	1,328.3

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 315 Aurora Medical Center - Grafton

Grafton, WI 53024			All GMS Ho	spitals	Analysis Are	a	Volume G	roup	FY 2023 vs. 2022	
Selected Financial Statistics		FY 2023	Value	Ratio	2A Value	Ratio	6 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$698,032,469	55.8%	48.2%	1.16	53.0%	1.05	44.9%	1.24	54.5%	1.03
Medical Assistance	\$94,725,574	7.6%	14.2%	0.53	11.4%	0.67	18.0%	0.42	7.9%	0.96
Commercial	\$426,087,074	34.1%	32.4%	1.05	32.8%	1.04	32.5%	1.05	34.9%	0.98
All Other	\$31,417,654	2.5%	5.2%	0.48	2.8%	0.90	4.6%	0.55	2.7%	0.92
Deductions as % of Total Gros	ss Patient Revenue									
Medicare	\$586,695,065	46.9%	37.1%	1.27	43.5%	1.08	35.8%	1.31	45.7%	1.03
Medical Assistance	\$81,067,904	6.5%	11.2%	0.58	9.4%	0.69	14.0%	0.46	6.8%	0.96
Commercial	\$223,642,429	17.9%	14.9%	1.20	15.9%	1.13	13.9%	1.29	17.8%	1.01
Charity Care	\$5,984,853	0.5%	0.7%	0.66	0.8%	0.58	0.5%	0.90	0.4%	1.13
Bad Debt	\$7,121,878	0.6%	0.8%	0.67	0.9%	0.64	0.8%	0.69	0.6%	0.88
All Other	\$15,177,840	1.2%	3.1%	0.39	1.8%	0.69	2.9%	0.42	1.6%	0.77
Total Deductions	\$919,689,969	73.6%	67.9%	1.08	72.2%	1.02	67.9%	1.08	72.9%	1.01
Other Revenue & Net Gains o										
Other Revenue as % of Tota		1.2%	6.4%	0.18	4.3%	0.27	6.1%	0.19	0.2%	5.81
Net Gains/Losses as % of N		0.1%	11.1%	0.01	N/A	N/A	10.0%	0.01	N/A	N/A
Expenses as % of Total Exper										
Salary/Fringe Benefits	\$101,909,096	39.4%	41.6%	0.95	38.8%	1.02	43.9%	0.90	39.6%	0.99
Supplies & Services	\$135,517,808	52.4%	52.7%	1.00	53.3%	0.98	49.1%	1.07	51.7%	1.01
Capital Component	\$21,133,553	8.2%	5.7%	1.42	7.9%	1.03	6.9%	1.18	8.7%	0.94
Fiscal Statistics										
Operating Margin (%)		22.7%	6.4%	3.57	9.2%	2.48	7.1%	3.20	16.8%	1.35
Total Hospital Net Income (%	<b>%</b> )	22.7%	7.1%	3.20	8.1%	2.79	7.8%	2.90	16.8%	1.35
Return on Equity (%)	· ,	9.3%	3.1%	3.02	4.9%	1.89	2.1%	4.40	6.5%	1.42
Current Ratio		29.9	2.9	10.40	12.4	2.42	2.2	13.53	29.9	1.00
Days in Net Patient Accounts	s Receivable	58.5	85.9	0.68	50.4	1.16	119.9	0.49	56.3	1.04
Average Payment Period		31.5	125.5	0.25	31.3	1.00	229.7	0.14	29.9	1.05
Equity Financing (%)		95.9%	57.8%	1.66	85.9%	1.12	53.3%	1.80	91.5%	1.05
Long-Term Debt to Equity Ra	atio	0.0	0.4	0.04	0.1	0.28	0.5	0.03	0.0	0.85
Times Interest Earned	ano	16.2	12.0	1.35	8.8	1.83	9.1	1.79	10.6	1.53
Total Asset Turnover		0.4	0.4	0.95	0.6	0.67	0.3	1.53	0.4	1.05
Average Age of Plant (Years	e)	12.6	19.6	0.64	11.9	1.06	25.3	0.50	12.0	1.05
Increase (Decrease) Total N		10.0%	3.9%	2.55	0.8%	12.04	4.1%	2.45	2.4%	4.26
Outpatient Gross Revenue (		64.8%	67.6%	0.96	68.7%	0.94	71.5%	0.91	63.8%	1.02
Net Revenue Statistics	70 OF TOTAL OF TY	04.070	07.070	0.90.	00.7.70			0.91	05.070	1.02
Inpatient Net Revenue per D	Nischarge	\$17,231	\$19,469	0.89	\$14,690	1.17	\$18,306	0.94	\$17,177	1.00
Inpatient Net Revenue per D		\$3,886	\$3,859	1.01	\$3,206	1.21	\$3,976	0.98	\$3,323	1.17
Outpatient Net Revenue per		\$1,286	\$875	1.47	\$7,200 \$746	1.72	\$752	1.71	\$1,257	1.02
		ψ1,200		-	Ψ140	: 1.72	•	-		1.02
Income State		0		ssets	<b>#</b> FC4 004 074			ties & Fun	d Balances	. 040 040
Gross Patient Revenue (GPR)	\$1,250,262,772		sh Equivalents		\$561,894,374		ent Liabilities			1,043,618
Less Deductions	\$919,689,969		Receivables		\$52,988,540		-Term Debt		\$12	2,738,826
Net Patient Revenue	\$330,572,803				\$821,788				000	\$0
Plus Other Revenue	\$3,954,074				#400 070 070	Subtotal			\$33	3,782,444
Total Revenue	\$334,526,879				\$192,870,078	!			<b>4-</b> 0-	7.044.570
Less Expenses	\$258,560,457	The state of the s			\$13,122,237				\$787	7,914,570
Non-Operating Gains/Losses	\$51,478				#004 007 c :=	Restricted Fund Balance			<b>*</b>	\$0
Net Income	\$76,017,900	Total Asset	S		\$821,697,017	Iotal	Liabilities & Fun	d Balance	\$821	1,697,014

# 038 Burnett Medical Center

257 W St George Avenue Grantsburg, WI 54840

715-463-5353

Fiscal Year: Type:

Control:

10/01 to 09/30

GMS Critical Access Hospital

Other Not-For-Profit

County: Analysis Area: Burnett Western Lake Superior (7)

Volume Group:

		All GMS Ho	spitals	Analysis	Area	Volume G	roup	FY 2023 vs.	. 2022
				7		1			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	12.0%	61.5%	0.20	31.6%	0.38	13.7%	0.88	12.6%	0.96
Obstetrics	0.0%	41.1%	N/A	23.2%	N/A	0.0%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	95.3%	N/A	0.0%	N/A
Total Hospital	12.0%	61.6%	0.20	33.6%	0.36	19.0%	0.63	12.6%	0.96
Average Census (Patients)									
Adult Medical-Surgical	2.0	24.9	0.08	6.2	0.33	1.7	1.21	2.1	0.96
Obstetrics	0.0	5.0	N/A	1.0	N/A	0.0	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.3	N/A	0.0	N/A
Total Hospital	2.0	44.9	0.05	7.7	0.26	2.5	0.83	2.1	0.96
Average Length of Stay (Days)									
Adult Medical-Surgical	3.7	4.5	0.82	4.5	0.83	3.5	1.07	3.6	1.02
Obstetrics	0.0	2.4	N/A	2.2	N/A	0.0	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	0.0	N/A	3.2	N/A	0.0	N/A
Total Hospital	3.7	4.9	0.77	4.7	0.79	4.4	0.84	3.6	1.02
Surgical Operations									
Inpatient	4	989	0.00	53	0.08	63	0.06	0	N/A
Outpatient	298	4,208	0.07	1,137	0.26	1,640	0.18	285	1.05
Inpatient as % of All Surgeries	1.3%	19.0%	0.07	4.4%	0.30	3.7%	0.36	0.0%	N/A
Outpatient Visits									
Non-Emergency Visits	22,956	131,799	0.17	38,279	0.60	15,186	1.51	25,620	0.90
Emergency Visits	3,689	16,822	0.22	7,241	0.51	3,910	0.94	3,834	0.96
Full-Time Equivalents (FTEs)									
Administrators	1.4	17.5	0.08	2.3	0.60	1.9	0.74	1.4	0.97
Nurses, Licensed	29.8	232.9	0.13	73.5	0.40	31.3	0.95	38.5	0.77
Ancillary Nursing Personnel	0.0	42.6	N/A	11.3	N/A	6.3	N/A	0.0	N/A
All Other Personnel	84.8	453.0	0.19	164.2	0.52	60.7	1.40	98.4	0.86
Total FTEs	116.0	746.0	0.16	251.4	0.46	100.2	1.16	138.4	0.84
FTEs per 100 Patient Census (Adjusted)									
Administrators	8.0	12.3	0.65	3.5	2.26	12.8	0.62	8.2	0.98
Nurses, Licensed	170.1	163.8	1.04	111.2	1.53	213.7	0.80	217.2	0.78
Ancillary Nursing Personnel	0.0	30.0	N/A	17.1	N/A	43.1	N/A	0.0	N/A
All Other Personnel	484.9	318.6	1.52	248.5	1.95	414.9	1.17	555.5	0.87
Total FTEs	663.0	524.6	1.26	380.3	1.74	684.6	0.97	780.9	0.85
Total Hospital:	Contract with:		Medi	care-certified Sv	wing Beds:		Newborn	Nursery:	

Beds Set Up & Staffed 17
Discharges 201
Inpatient Days 747

Contract with:

Health Maintenance

Organization (HMO)

Preferred Provider

Organization (PPO)

Yes Yes dicare-certified Swing Beds: Average Beds Used Discharges Inpatient Days 2 Bassir 31 Total E 318 Newbo

Bassinets 0
Total Births 0
Newborn Days 0

#### 038 Burnett Medical Center

Grantsburg, WI 54840

	Level of	Beds Set Up & Staffed	Discharges &	Patient Days	Occupancy	Average Census	Average Length of Stay
Inpatient Service Area	Service*	09/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	17	201	747	12.0%	2.0	3.7
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	5	0	0	0	0.0%	0.0	0.0
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	1	1	1.4	Surgical Personnel		2	0	2.0
Physicians & Dentists	3	0	3.0	Radiological Services Personnel		5	2	5.9
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		0	0	0.0
Dental Hygienists	0	0	0.0	Occupational Therapists		0	2	0.7
Registered Nurses	19	9	21.3	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	1	0.6	Physical Therapists		0	2	0.9
Licensed Practical Nurses	2	4	3.1	Physical Therapy Assistants/Aides		1	0	1.0
Ancillary Nursing Personnel	0	0	0.0	Recreational Therapists		0	0	0.0
Physician Assistants	0	2	8.0	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	4	2	4.8	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	1	8.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		1	3	2.2
Health Info Mgmt-Administrators/Technicians	3	0	3.0	All Other Personnel		43	18	50.1
Pharmacy Personnel	3	8	4.7					
Clinical Laboratory Personnel	4	6	7.8		Total	93	62	116.0

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 038 Burnett Medical Center

Grantsburg, WI 54840			All GMS Hos	spitals	Analysis Are	a	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	7 Value	Ratio	1 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$18,487,688	47.8%	48.2%	0.99	52.4%	0.91	44.4%	1.08	48.7%	0.98
Medical Assistance	\$7,840,469	20.3%	14.2%	1.43	16.1%	1.26	14.1%	1.43	20.1%	1.01
Commercial	\$9,052,856	23.4%	32.4%	0.72	25.8%	0.91	37.2%	0.63	23.2%	1.01
All Other	\$3,267,239	8.5%	5.2%	1.62	5.6%	1.51	4.3%	1.98	8.0%	1.06
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$8,096,899	21.0%	37.1%	0.57	28.7%	0.73	25.2%	0.83	20.2%	1.04
Medical Assistance	\$4,631,852	12.0%	11.2%	1.07	11.1%	1.08	10.0%	1.20	12.1%	0.99
Commercial	\$2,773,799	7.2%	14.9%	0.48	5.9%	1.22	12.1%	0.60	6.4%	1.12
Charity Care	\$67,164	0.2%	0.7%	0.24	0.4%	0.43	0.3%	0.52	0.1%	1.40
Bad Debt	\$704,619	1.8%	0.8%	2.15	1.5%	1.22	0.8%	2.19	2.5%	0.74
All Other	\$998,083	2.6%	3.1%	0.82	2.7%	0.97	3.5%	0.75	2.7%	0.97
Total Deductions	\$17,272,416	44.7%	67.9%	0.66	50.3%	0.89	51.9%	0.86	44.0%	1.02
Other Revenue & Net Gains of	or Losses									
Other Revenue as % of Total	al Revenue	1.0%	6.4%	0.16	1.5%	0.66	3.9%	0.26	1.1%	0.94
Net Gains/Losses as % of N	let Income	15.2%	11.1%	1.37	27.6%	0.55	5.4%	2.83	54.6%	0.28
Expenses as % of Total Expe	nses									
Salary/Fringe Benefits	\$10,426,150	49.2%	41.6%	1.18	49.7%	0.99	47.1%	1.04	54.3%	0.91
Supplies & Services	\$9,425,995	44.5%	52.7%	0.85	43.4%	1.03	43.9%	1.01	39.2%	1.14
Capital Component	\$1,326,165	6.3%	5.7%	1.09	6.9%	0.91	9.0%	0.70	6.5%	0.96
Fiscal Statistics	•									
Operating Margin (%)		1.9%	6.4%	0.30	9.6%	0.20	7.7%	0.25	4.2%	0.46
Total Hospital Net Income (	%)	2.3%	7.1%	0.32	12.8%	0.18	8.1%	0.28	8.7%	0.26
Return on Equity (%)		2.1%	3.1%	0.70	1.6%	1.34	8.5%	0.25	7.9%	0.27
Current Ratio		2.6	2.9	0.91	1.3	1.95	2.4	1.08	2.4	1.07
Days in Net Patient Account	ts Receivable	56.4	85.9	0.66	276.9	0.20	60.0	0.94	54.2	1.04
Average Payment Period		64.1	125.5	0.51	717.7	0.09	45.4	1.41	93.5	0.69
Equity Financing (%)		48.6%	57.8%	0.84	40.6%	1.20	37.9%	1.28	44.6%	1.09
Long-Term Debt to Equity R	atio	0.6	0.4	1.64	0.9	0.74	1.0	0.62	0.7	0.87
Times Interest Earned		3.1	12.0	0.25	29.2	0.10	7.3	0.42	9.6	0.32
Total Asset Turnover		0.9	0.4	2.19	0.1	7.77	1.0	0.90	0.9	1.09
Average Age of Plant (Years	s)	22.1	19.6	1.13	54.5	0.41	5.6	3.94	21.1	1.05
Increase (Decrease) Total N	let Patient Revenue	2.6%	3.9%	0.66	7.7%	0.34	7.6%	0.34	9.0%	0.29
Outpatient Gross Revenue	(% of Total GPR)	88.7%	67.6%	1.31	88.6%	1.00	83.4%	1.06	88.4%	1.00
Net Revenue Statistics										
Inpatient Net Revenue per [		\$16,010	\$19,469	0.82	\$17,278	0.93	\$20,257	0.79	\$16,359	0.98
Inpatient Net Revenue per [	Day	\$3,627	\$3,859	0.94	\$3,301	1.10	\$3,306	1.10	\$4,154	0.87
Outpatient Net Revenue per	r Visit	\$689	\$875	0.79	\$1,111	0.62	\$992	0.69	\$604	1.14
Income Stat	ement			sets			Liabili	ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$38,648,252	Cash & Ca	sh Equivalents		\$4,775,887	Curre	nt Liabilities		\$3	3,572,552
Less Deductions	\$17,272,416	Net Patient	t Receivables		\$3,302,932	: Long-	Term Debt		\$7	7,169,825
Net Patient Revenue	\$21,375,836	Other Rece	eivables		\$62,565	Other	Liabilities		\$1	1,104,419
Plus Other Revenue	\$219,015					Sub	total		\$11	1,846,796
Total Revenue	\$21,594,851	Land, Build	lings & Equipmen	nt (Net)	\$9,599,881					
Less Expenses	\$21,178,310	Other Asse	ets		\$5,301,807		stricted Fund Ba		\$11	1,196,276
Non-Operating Gains/Losses	\$74,480					Restr	icted Fund Bala	nce		\$46,001
Net Income	\$491,021	Total Asset	S		\$23,043,072	Total	Liabilities & Fun	d Balance	\$23	3,043,072

### 197 Aurora BayCare Medical Center

2845 Greenbrier Drive Green Bay, WI 54311 920-288-8000

Inpatient Days

41,956

Preferred Provider

Organization (PPO)

Fiscal Year: 01/01 to 12/31

Control:

Type: GMS

General Medical & Surgical

Partnership

Inpatient Days

0

2,033

**Newborn Days** 

County: Analysis Area:

Brown Northeastern (4)

Volume Group:

920-200-0000		COIL	ioi. F	artificistif			-	·	
		All GMS H	ospitals	Analysis	Area	Volume G	roup	FY 2023 vs. 2022	
			•	4		7	•		
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	72.9%	61.5%	1.19	54.9%	1.33	75.8%	0.96	74.7%	0.98
Obstetrics	47.6%	41.1%	1.16	36.7%	0.30	51.5%	0.92	45.3%	1.05
Pediatrics	0.0%	67.0%	N/A	19.4%	N/A	55.6%	N/A	0.0%	N/A
Total Hospital	62.8%	61.6%	1.02	53.2%	1.18	70.4%	0.89	61.9%	1.02
Average Census (Patients)									
Adult Medical-Surgical	65.6	24.9	2.63	24.8	2.65	100.5	0.65	67.2	
Obstetrics	10.9	5.0	2.18	4.3	2.53	13.4	0.82	10.4	
Pediatrics	0.0	1.7	N/A	0.4	N/A	4.8	N/A	0.0	N/A
Total Hospital	114.9	44.9	2.56	44.4	2.59	190.9	0.60	117.6	0.98
Average Length of Stay (Days)									
Adult Medical-Surgical	4.2	4.5	0.93	4.0	1.05	4.8	0.88	4.7	0.90
Obstetrics	2.7	2.4	1.13	2.4	1.14	2.5	1.10	2.5	1.11
Pediatrics	0.0	3.8	N/A	2.9	N/A	4.2	N/A	0.0	N/A
Total Hospital	4.9	4.9	1.00	4.3	1.14	5.2	0.94	5.2	0.93
Surgical Operations									
Inpatient	2,908	989	2.94	829	3.51	3,644	0.80	2,638	1.10
Outpatient	16,106	4,208	3.83	6,019	2.68	11,922	1.35	15,195	1.06
Inpatient as % of All Surgeries	15.3%	19.0%	0.80	12.1%	1.26	23.4%	0.65	14.8%	1.03
Outpatient Visits									
Non-Emergency Visits	452,160	131,799	3.43	197,548	2.29	419,931	1.08	445,661	1.01
Emergency Visits	30,588	16,822	1.82	18,660	1.64	42,605	0.72	30,275	1.01
Full-Time Equivalents (FTEs)									
Administrators	28.0	17.5	1.60	19.4	1.44	59.1	0.47	25.0	1.12
Nurses, Licensed	694.9	232.9	2.98	276.2	2.52	886.0	0.78	656.8	1.06
Ancillary Nursing Personnel	114.3	42.6	2.68	44.0	2.60	175.9	0.65	108.9	1.05
All Other Personnel	938.7	453.0	2.07	479.5	1.96	1,728.4	0.54	898.3	1.04
Total FTEs	1,775.8	746.0	2.38	819.1	2.17	2,849.5	0.62	1,689.0	1.05
FTEs per 100 Patient Census (Ad	djusted)								
Administrators	7.8	12.3	0.64	10.2	0.77	11.2	0.70	6.2	
Nurses, Licensed	194.4	163.8	1.19	144.4	1.35	167.8	1.16	162.6	
Ancillary Nursing Personnel	32.0	30.0	1.07	23.0	1.39	33.3	0.96	27.0	1.19
All Other Personnel	262.6	318.6	0.82	250.7	1.05	327.4	0.80	222.4	
Total FTEs	496.8	524.6	0.95	428.2	1.16	539.8	0.92	418.1	1.19
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	Nursery:	
Beds Set Up & Staffed	183 Health Maintenand	e V		verage Beds Us	ed	0	Bassi		26
Discharges 8	3,626 Organization (HM	иO) Yes	D	ischarges		0	Total	Births	1,393
loon official Doors	. 050		1	4: 4 D		^	N.Ll.	D	0.000

Yes

# **197 Aurora BayCare Medical Center** Green Bay, WI 54311

•		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	90	5,642	23,938	72.9%	65.6	4.2
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	23	1,458	3,993	47.6%	10.9	2.7
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	36	1,316	9,147	69.6%	25.1	7.0
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	1	18	167	4,316	65.7%	11.8	25.8
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	2	16	219	562	9.6%	1.5	2.6

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	28	0	28.0	Surgical Personnel	67	24	76.9
Physicians & Dentists	70	14	75.2	Radiological Services Personnel	77	40	100.5
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	28	14	32.8
Dental Hygienists	0	0	0.0	Occupational Therapists	7	3	8.4
Registered Nurses	482	261	615.8	Occupational Therapy Assistants/Aides	2	0	2.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists	5	4	7.1
Licensed Practical Nurses	26	12	33.3	Physical Therapy Assistants/Aides	2	5	5.0
Ancillary Nursing Personnel	78	136	114.3	Recreational Therapists	0	0	0.0
Physician Assistants	7	0	7.0	Dietitians & Nutritionists	7	3	9.5
Nurse Practitioners	29	4	31.7	Psychologists	0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers	9	3	9.0
Clinical Nurse Specialists	6	15	14.0	All Other Health Professionals	94	42	105.1
Health Info Mgmt-Administrators/Technicians	19	2	19.9	All Other Personnel	225	124	284.4
Pharmacy Personnel	49	16	53.9				
Clinical Laboratory Personnel	76	13	82.2		Total 1,439	761	1,775.8

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 197 Aurora BayCare Medical Center

197 Aurora BayCare Medical Co Green Bay, WI 54311			All GMS Hos	spitals	Analysis Are	а	Volume Gr	oup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	4 Value	Ratio	7 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$904,298,092	46.5%	48.2%	0.97	48.2%	0.96	48.7%	0.95	45.8%	1.01
Medical Assistance	\$228,207,158	11.7%	14.2%	0.83	12.5%	0.94	13.0%	0.90	12.0%	0.98
Commercial	\$677,101,251	34.8%	32.4%	1.08	33.9%	1.03	32.4%	1.08	35.7%	0.97
All Other	\$134,414,832	6.9%	5.2%	1.32	5.4%	1.27	5.9%	1.17	6.5%	1.07
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$739,752,423	38.1%	37.1%	1.03	37.4%	1.02	38.0%	1.00	37.1%	1.03
Medical Assistance	\$188,856,653	9.7%	11.2%	0.87	10.1%	0.96	10.4%	0.93	9.9%	0.98
Commercial	\$326,745,658	16.8%	14.9%	1.13	15.8%	1.06	15.8%	1.06	16.2%	1.03
Charity Care	\$12,066,047	0.6%	0.7%	0.85	0.5%	1.17	0.8%	0.77	0.5%	1.19
Bad Debt	\$12,874,519	0.7%	0.8%	0.78	0.8%	0.85	0.8%	0.85	0.5%	1.38
All Other	\$86,592,856	4.5%	3.1%	1.42	3.5%	1.26	3.4%	1.32	4.4%	1.01
Total Deductions	\$1,366,888,156	70.3%	67.9%	1.04	68.2%	1.03	69.2%	1.02	68.6%	1.02
Other Revenue & Net Gains o		:					<del></del>	::::		
Other Revenue as % of Total		2.8%	6.4%	0.44	3.6%	0.77	7.4%	0.38	2.8%	1.01
Net Gains/Losses as % of N		7.0%	11.1%	0.63	14.6%	0.48	7.6%	0.92	N/A	N/A
Expenses as % of Total Expenses										
Salary/Fringe Benefits	\$179,848,291	38.5%	41.6%	0.93	43.1%	0.89	40.0%	0.96	38.6%	1.00
Supplies & Services	\$260,149,206	55.7%	52.7%	1.06	50.8%	1.10	54.9%	1.01	56.1%	0.99
Capital Component	\$27,304,633	5.8%	5.7%	1.02	6.2%	0.95	5.1%	1.15	5.4%	1.09
Fiscal Statistics	Ψ21,004,0001			1.02	0.2.70	. 0.50	0.170	!:!Ÿ		
Operating Margin (%)		21.3%	6.4%	3.35	10.1%	2.11	5.8%	3.66	19.9%	1.07
Total Hospital Net Income (9	%)	22.5%	7.1%	3.17	11.6%	1.94	6.3%	3.60	18.5%	1.22
Return on Equity (%)	,o)	23.0%	3.1%	7.53	7.9%	2.91	4.7%	4.95	17.1%	1.35
Current Ratio		7.8	2.9	2.70	6.2	1.26	5.7	1.37	9.2	0.84
Days in Net Patient Account	s Peceivable	60.2	85.9	0.70	54.4	1.11	57.7	1.04	65.0	0.04
Average Payment Period	S Neceivable	38.7	125.5	0.70	44.2	0.88	46.2	0.84	34.6	1.12
Equity Financing (%)		84.1%	57.8%	1.46	79.9%	1.05	72.7%	1.16	73.1%	1.12
Long-Term Debt to Equity R	otio	04.170	0.4	0.14	0.1	0.38	0.2	0.29	73.1% 0.1	0.54
Times Interest Earned	allo	89.5		1		4.98	12.2		48.6	
Total Asset Turnover			12.0 0.4	7.44 2.35	18.0		0.7	7.31		1.84
		1.0			0.7	1.51		1.36	0.9	1.07
Average Age of Plant (Years		11.8	19.6	0.60	11.5	1.03	13.4	0.88	10.5	1.13
Increase (Decrease) Total N		3.4%	3.9%	0.87	3.8%	0.91	3.5%	0.99	2.2%	1.59
Outpatient Gross Revenue (	% of Total GPR)	72.5%	67.6%	1.07	75.5%	0.96	62.1%	1.17	72.3%	1.00
Net Revenue Statistics	S	000 040	<b>040 400</b>	4.40	044744	4.50	000 450	0.00	<b>004 707</b>	4.04
Inpatient Net Revenue per D		\$22,019	\$19,469	1.13	\$14,714	1.50	\$22,156	0.99	\$21,727	1.01
Inpatient Net Revenue per D		\$5,299	\$3,859	1.37	\$3,218	1.65	\$4,083	1.30	\$4,354	1.22
Outpatient Net Revenue per	Visit	\$829	\$875	0.95	\$732	1.13	\$987	0.84	\$817	1.01
Income State	ement		As	sets		1	Liabili	ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$1,944,021,331		sh Equivalents		\$258,588,867		nt Liabilities			7,410,949
_ess Deductions	\$1,366,888,156		Receivables		\$95,241,602	: Long-	Term Debt		\$27	7,905,243
Net Patient Revenue	\$577,133,175	Other Rece	eivables		\$336,737	Other	Liabilities		\$18	3,792,066
Plus Other Revenue	\$16,713,643					Sub	total		\$94	1,108,258
Total Revenue	\$593,846,818	Land, Build	lings & Equipmen	nt (Net)	\$217,902,200					
Less Expenses	\$467,302,130	Other Asse	ets		\$18,553,114	Unres	stricted Fund Ba	ance	\$496	5,514,262
Non-Operating Gains/Losses	\$9,452,466	i				Restr	icted Fund Balaı	nce		\$0
Net Income	\$135,997,154	Total Asset	S		\$590,622,520	Total	Liabilities & Fun	d Balance	\$590	),622,520

039 Bellin Hospital 744 S Webster Ave

Green Bay, WI 54301 920-433-3500

Fiscal Year: Type:

10/01 to 09/30 GMS

General Medical & Surgical

County: Analysis Area: Brown Northeastern (4)

Volume Group:

920-433-3300		Contro	Ji. U	illel Not-For-Fit	ли. -				
		All GMS Ho	spitals	Analysis	Area	Volume G	roup	FY 2023	vs. 2022
				4		7			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	56.8%	61.5%	0.92	54.9%	1.04	75.8%	0.75	64.4%	0.88
Obstetrics	52.9%	41.1%	1.29	36.7%	0.26	51.5%	1.03	48.4%	1.09
Pediatrics	14.7%	67.0%	0.22	19.4%	0.76	55.6%	0.27	10.1%	1.45
Total Hospital	52.1%	61.6%	0.84	53.2%	0.98	70.4%	0.74	57.0%	0.91
Average Census (Patients)									
Adult Medical-Surgical	49.5	24.9	1.98	24.8	1.99	100.5	0.49	56.0	0.88
Obstetrics	9.5	5.0	1.90	4.3	2.20	13.4	0.71	8.7	1.09
Pediatrics	1.3	1.7	0.77	0.4	3.28	4.8	0.77	0.9	1.45
Total Hospital	98.4	44.9	2.19	44.4	2.22	190.9	0.52	107.7	0.91
Average Length of Stay (Days)									
Adult Medical-Surgical	3.8	4.5	0.84	4.0	0.94	4.8	0.79	4.6	0.84
Obstetrics	2.4	2.4	1.00	2.4	1.01	2.5	0.97	2.4	1.00
Pediatrics	2.3	3.8	0.60	2.9	0.77	4.2	0.55	2.1	1.10
Total Hospital	4.2	4.9	0.88	4.3	1.00	5.2	0.82	4.9	0.86
Surgical Operations									
Inpatient	2,348	989	2.37	829	2.83	3,644	0.64	2,146	1.09
Outpatient	25,780	4,208	6.13	6,019	4.28	11,922	2.16	22,410	1.15
Inpatient as % of All Surgeries	8.3%	19.0%	0.44	12.1%	0.69	23.4%	0.36	8.7%	0.96
Outpatient Visits									
Non-Emergency Visits	1,148,827	131,799	8.72	197,548	5.82	419,931	2.74	1,271,117	0.90
Emergency Visits	33,079	16,822	1.97	18,660	1.77	42,605	0.78	32,460	1.02
Full-Time Equivalents (FTEs)									
Administrators	46.1	17.5	2.64	19.4	2.37	59.1	0.78	37.7	1.23
Nurses, Licensed	1,112.8	232.9	4.78	276.2	4.03	886.0	1.26	1,062.9	1.05
Ancillary Nursing Personnel	106.8	42.6	2.51	44.0	2.43	175.9	0.61	93.0	1.15
All Other Personnel	2,305.4	453.0	5.09	479.5	4.81	1,728.4	1.33	1,952.3	1.18
Total FTEs	3,571.1	746.0	4.79	819.1	4.36	2,849.5	1.25	3,145.8	1.14
FTEs per 100 Patient Census (Adjusted)									
Administrators	7.3	12.3	0.60	10.2	0.72	11.2	0.65	5.8	1.26
Nurses, Licensed	176.8	163.8	1.08	144.4	1.22	167.8	1.05	164.7	1.07
Ancillary Nursing Personnel	17.0	30.0	0.57	23.0	0.74	33.3	0.51	14.4	1.18
All Other Personnel	366.3	318.6	1.15	250.7	1.46	327.4	1.12	302.6	1.21
Total FTEs	567.5	524.6	1.08	428.2	1.33	539.8	1.05	487.5	1.16
Total Hospital:	Contract with:		Medic	care-certified S	wing Beds:		Newborn	Nursery:	
Beds Set Up & Staffed 189	Health Maintenance		A۱	verage Beds Us	ed	0	Bassii		47
Discharges 9.440	Onnenia etien (LIMO	.、Yes		iaabaraaa		0			1 605

Discharges 8,449 Inpatient Days 35,908

Organization (HMO) Preferred Provider Organization (PPO)

Yes Yes Discharges Inpatient Days 0 Total Births 0 Newborn Days

1,625 2,536

**039 Bellin Hospital** Green Bay, WI 54301

•		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	09/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	87	4,719	18,050	56.8%	49.5	3.8
Orthopedic	1	30	1,157	5,375	49.1%	14.7	4.6
Rehabilitation & Physical Medicine	1	14	243	3,400	66.5%	9.3	14.0
Hospice	5	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	1	9	212	484	14.7%	1.3	2.3
Obstetrics	1	18	1,430	3,476	52.9%	9.5	2.4
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0		0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	5	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	1	17	688	4,611	74.3%	12.6	6.7
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	14	225	512	10.0%	1.4	2.3
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	45	3	46.1	Surgical Personnel	37	15	43.1
Physicians & Dentists	135	25	145.9	Radiological Services Personnel	67	45	81.8
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	8	7	9.9
Dental Hygienists	0	0	0.0	Occupational Therapists	24	6	25.7
Registered Nurses	653	345	807.1	Occupational Therapy Assistants/Aides	2	2	3.4
Certified Nurse Midwives	5	0	5.0	Physical Therapists	69	16	75.1
Licensed Practical Nurses	138	51	160.8	Physical Therapy Assistants/Aides	11	4	13.1
Ancillary Nursing Personnel	43	157	106.8	Recreational Therapists	0	0	0.0
Physician Assistants	40	14	44.7	Dietitians & Nutritionists	19	2	19.3
Nurse Practitioners	111	30	123.9	Psychologists	0	0	0.0
Certified Registered Nurse Anesthetists	13	0	13.0	Social Workers	23	10	28.5
Clinical Nurse Specialists	3	0	3.0	All Other Health Professionals	341	122	394.5
Health Info Mgmt-Administrators/Technicians	87	0	87.0	All Other Personnel	940	317	1,078.5
Pharmacy Personnel	42	11	47.5				
Clinical Laboratory Personnel	72	32	83.7		Total 3,040	1,239	3,571.1

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

	039	<b>Bellin</b>	Hos	pital
--	-----	---------------	-----	-------

039 Bellin Hospital					•		•			
Green Bay, WI 54301			All GMS Ho	spitals	Analysis Are	ea	Volume Group		FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	4 Value	Ratio	7 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue		75.55		7 0		10			
Medicare	\$812,283,536	44.9%	48.2%	0.93	48.2%	0.93	48.7%	0.92	43.2%	1.04
Medical Assistance	\$200,429,545	11.1%	14.2%	0.78	12.5%	0.89	13.0%	0.85	11.3%	0.98
Commercial	\$693,719,981	38.4%	32.4%	1.18	33.9%	1.13	32.4%	1.19	40.0%	0.96
All Other	\$101,627,079	5.6%	5.2%	1.07	5.4%	1.03	5.9%	0.95	5.4%	1.04
Deductions as % of Total Gro										
Medicare	\$603,212,837	33.4%	37.1%	0.90	37.4%	0.89	38.0%	0.88	31.4%	1.06
Medical Assistance	\$156,188,219	8.6%	11.2%	0.77	10.1%	0.85	10.4%	0.83	8.8%	0.99
Commercial	\$270,882,412	15.0%	14.9%	1.00	15.8%	0.95	15.8%	0.95	14.4%	1.04
Charity Care	\$11,015,016	0.6%	0.7%	0.83	0.5%	1.15	0.8%	0.76	1.1%	0.57
Bad Debt	\$13,091,924	0.7%	0.8%	0.85	0.8%	0.93	0.8%	0.93	1.3%	0.57
All Other	\$63,703,652	3.5%	3.1%	1.13	3.5%	1.00	3.4%	1.05	2.9%	1.20
Total Deductions	\$1,118,094,060	61.8%	67.9%	0.91	68.2%	0.91	69.2%	0.89	59.8%	1.03
	•	01.070	07.970	0.91	00.270	0.91	09.270	0.09	39.070	
Other Revenue & Net Gains of Other Revenue as % of Total		3.3%	6.40/	0.52	2 60/	0.00	7 40/	0.45	2.00/	0.07
			6.4%		3.6%	0.92	7.4% 7.6%		3.9%	0.87
Net Gains/Losses as % of N		76.9%	11.1%	6.94	14.6%	5.27	7.0%	10.16	286.2%	0.27
Expenses as % of Total Expe		E0 70/	44.00/	4 44	40.40/	4.00	40.00/	4 47	E0 00/	4.04
Salary/Fringe Benefits	\$414,431,039	58.7%	41.6%	1.41	43.1%	1.36	40.0%	1.47	58.3%	1.01
Supplies & Services	\$250,596,930	35.5%	52.7%	0.67	50.8%	0.70	54.9%	0.65	35.6%	1.00
Capital Component	\$40,546,006	5.7%	5.7%	1.00	6.2%	0.93	5.1%	1.13	6.1%	0.94
Fiscal Statistics										
Operating Margin (%)		1.1%	6.4%	0.18	10.1%	0.11	5.8%	0.20	1.9%	0.60
Total Hospital Net Income (	%)	4.8%	7.1%	0.67	11.6%	0.41	6.3%	0.76	-1.1%	N/A
Return on Equity (%)		3.3%	3.1%	1.08	7.9%	0.42	4.7%	0.71	-0.8%	N/A
Current Ratio		3.8	2.9	1.31	6.2	0.61	5.7	0.66	3.2	1.16
Days in Net Patient Accoun	ts Receivable	54.0	85.9	0.63	54.4	0.99	57.7	0.94	49.8	1.08
Average Payment Period		56.9	125.5	0.45	44.2	1.29	46.2	1.23	55.9	1.02
Equity Financing (%)		59.7%	57.8%	1.03	79.9%	0.75	72.7%	0.82	67.0%	0.89
Long-Term Debt to Equity R	Ratio	0.5	0.4	1.22	0.1	3.27	0.2	2.43	0.3	1.60
Times Interest Earned		7.3	12.0	0.60	18.0	0.40	12.2	0.59	-0.1	N/A
Total Asset Turnover		0.7	0.4	1.56	0.7	1.00	0.7	0.90	0.8	0.88
Average Age of Plant (Years	s)	10.0	19.6	0.51	11.5	0.87	13.4	0.74	9.2	1.08
Increase (Decrease) Total N	let Patient Revenue	5.6%	3.9%	1.43	3.8%	1.50	3.5%	1.63	4.3%	1.30
Outpatient Gross Revenue	(% of Total GPR)	83.1%	67.6%	1.23	75.5%	1.10	62.1%	1.34	82.1%	1.01
Net Revenue Statistics	• • • • • • • • • • • • • • • • • • • •									
Inpatient Net Revenue per I	Discharge	\$14,927	\$19,469	0.77	\$14,714	1.01	\$22,156	0.67	\$14,616	1.02
Inpatient Net Revenue per I		\$3,247	\$3,859	0.84	\$3,218	1.01	\$4,083	0.80	\$2,765	1.17
Outpatient Net Revenue pe	r Visit	\$488	\$875	0.56	\$732	0.67	\$987	0.49	\$427	1.14
Income Stat		1	•	ssets	·	1		1	d Balances	
Gross Patient Revenue (GPR)	\$1,808,060,139	Cash & Ca	sh Equivalents	33013	\$200,182,382	Curre	nt Liabilities	ilios a i ali		5,417,009
Less Deductions	\$1,118,094,060		t Receivables		\$102,000,813		Term Debt			7,596,951
Net Patient Revenue	\$689,966,079	Other Rece			\$3,829,189	,	Liabilities			9,526,176
Plus Other Revenue		Outlet Nece	Sivables		ψ3,029,109		total			
Total Revenue	\$23,804,155 \$713,770,235	Land Build	dings & Equipmer	at (Net)	\$401,475,616	Sub	notal		φ <del>4</del> 32	2,540,136
Less Expenses		Other Asse		ir (INCI)	\$366,381,877	Unros	stricted Fund Ba	lance	<b>¢</b> 644	1,329,741
Non-Operating Gains/Losses	\$705,573,975 \$27,214,546	Culci Asse	,10		ψυσο,υστ,σ77		icted Fund Bala			
	\$27,214,546 \$35,410,806	Total Asset	·c		¢1 072 060 077					5,433,998
Net Income	\$35,410,806	Total Asset	.5		\$1,073,869,877	iotal	Liabilities & Fun	iu Daiarice	\$1,073	3,869,877

### 041 St Mary's Hospital Medical Center

1726 Shawano Avenue Green Bay, WI 54303 920-498-4200

Fiscal Year: Type:

Control:

07/01 to 06/30 GMS

General Medical & Surgical

Religious Organization

County: Analysis Area: Brown

Northeastern (4)

Volume Group:

		All GMS Ho	spitals	Analysis Area 4		Volume Group 5		FY 2023 vs.	. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	<del>ا</del> Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	50.9%	61.5%	0.83	54.9%	0.93	54.8%	0.93	61.6%	0.83
Obstetrics	0.0%	41.1%	N/A	36.7%	N/A	34.5%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	19.4%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	53.3%	61.6%	0.87	53.2%	1.00	59.6%	0.89	63.8%	0.83
Average Census (Patients)		<del></del>	9. 9						
Adult Medical-Surgical	32.6	24.9	1.31	24.8	1.31	15.8	2.06	34.5	0.94
Obstetrics	0.0	5.0	N/A	4.3	N/A	2.9	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	0.4	N/A	0.0	N/A	0.0	N/A
Total Hospital	38.4	44.9	0.85	44.4	0.87	29.6	1.30	40.9	0.94
Average Length of Stay (Days)									
Adult Medical-Surgical	4.1	4.5	0.90	4.0	1.01	4.2	0.98	4.4	0.93
Obstetrics	0.0	2.4	N/A	2.4	N/A	2.3	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	2.9	N/A	0.0	N/A	0.0	N/A
Total Hospital	4.4	4.9	0.91	4.3	1.04	4.4	1.01	4.8	0.91
Surgical Operations									
Inpatient	501	989	0.51	829	0.60	409	1.22	413	1.21
Outpatient	5,404	4,208	1.28	6,019	0.90	2,735	1.98	5,767	0.94
Inpatient as % of All Surgeries	8.5%	19.0%	0.45	12.1%	0.70	13.0%	0.65	6.7%	1.27
Outpatient Visits									
Non-Emergency Visits	68,882	131,799	0.52	197,548	0.35	92,528	0.74	68,599	1.00
Emergency Visits	22,141	16,822	1.32	18,660	1.19	17,976	1.23	22,510	0.98
Full-Time Equivalents (FTEs)									
Administrators	11.9	17.5	0.68	19.4	0.61	12.7	0.94	13.2	0.90
Nurses, Licensed	136.1	232.9	0.58	276.2	0.49	137.2	0.99	130.9	1.04
Ancillary Nursing Personnel	31.6	42.6	0.74	44.0	0.72	29.9	1.06	29.4	1.07
All Other Personnel	203.1	453.0	0.45	479.5	0.42	239.1	0.85	207.6	0.98
Total FTEs	382.7	746.0	0.51	819.1	0.47	418.9	0.91	381.1	1.00
FTEs per 100 Patient Census (Adjusted)									
Administrators	8.2	12.3	0.66	10.2	0.80	10.9	0.75	8.8	0.93
Nurses, Licensed	93.2	163.8	0.57	144.4	0.65	117.7	0.79	87.3	1.07
Ancillary Nursing Personnel	21.6	30.0	0.72	23.0	0.94	25.6	0.84	19.6	1.10
All Other Personnel	139.1	318.6	0.44	250.7	0.55	205.0	0.68	138.4	1.00
Total FTEs	262.0	524.6	0.50	428.2	0.61	359.2	0.73	254.2	1.03
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	Nursery:	

Beds Set Up & Staffed 72 Discharges 3,168 Inpatient Days 14,009

Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

Yes Yes Medicare-certified Swing Beds: Average Beds Used Discharges Inpatient Days

0 Bassinets 0 **Total Births** 0 Newborn Days

0

0

0

# **041 St Mary's Hospital Medical Center** Green Bay, WI 54303

		Beds Set Up				Average	Average	
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay	
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)	
General Medical-Surgical								
Adult Medical-Surgical, Acute	1	64	2,917	11,882	50.9%	32.6	4.1	
Orthopedic	2	0	0	0	0.0%	0.0	0.0	
Rehabilitation & Physical Medicine	4	0	0	0	0.0%	0.0	0.0	
Hospice	4	0	0	0	0.0%	0.0	0.0	
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0	
Other Acute	5	0	0	0	0.0%	0.0	0.0	
Pediatric, acute	3	0	0	0	0.0%	0.0	0.0	
Obstetrics	3	0	0	0	0.0%	0.0	0.0	
Psychiatric	5	0	0	0	0.0%	0.0	0.0	
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0	
ICU/CCU								
Medical-Surgical Intensive Care	2	8	251	2,127	72.8%	5.8	8.5	
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0	
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0	
Burn Care	5	0	0	0	0.0%	0.0	0.0	
Mixed Intensive Care	1	0	0	0	0.0%	0.0	0.0	
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0	
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0	
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0	
Subacute care	5	0	0	0	0.0%	0.0	0.0	
Other inpatient	5	0	0	0	0.0%	0.0	0.0	

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	9	8	11.9	Surgical Personnel	4	18	15.0
Physicians & Dentists	0	0	0.0	Radiological Services Personnel	6	29	20.2
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	3	7	7.2
Dental Hygienists	0	0	0.0	Occupational Therapists	0	5	2.7
Registered Nurses	52	149	135.7	Occupational Therapy Assistants/Aides	0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists	1	7	5.5
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides	1	0	1.0
Ancillary Nursing Personnel	12	36	31.6	Recreational Therapists	0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists	2	2	3.1
Nurse Practitioners	0	3	0.4	Psychologists	0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers	0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals	8	29	22.2
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel	61	46	86.6
Pharmacy Personnel	5	8	8.6				
Clinical Laboratory Personnel	17	10	24.0	1	otal 181	370	382.7

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

# 041 St Mary's Hospital Medical Center

Green Bay, WI 54303			All GMS Hos	spitals	Analysis Are	a	Volume G	oup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	4 Value	Ratio	5 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$227,729,565	48.3%	48.2%	1.00	48.2%	1.00	51.3%	0.94	47.4%	1.02
Medical Assistance	\$60,773,127	12.9%	14.2%	0.91	12.5%	1.03	15.3%	0.84	12.1%	1.07
Commercial	\$159,441,061	33.8%	32.4%	1.05	33.9%	1.00	29.5%	1.15	35.8%	0.95
All Other	\$23,266,200	4.9%	5.2%	0.94	5.4%	0.91	3.8%	1.29	4.7%	1.05
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$176,064,618	37.4%	37.1%	1.01	37.4%	1.00	39.7%	0.94	35.6%	1.05
Medical Assistance	\$51,587,084	10.9%	11.2%	0.98	10.1%	1.08	12.1%	0.90	10.0%	1.09
Commercial	\$87,388,017	18.5%	14.9%	1.24	15.8%	1.17	13.1%	1.41	19.3%	0.96
Charity Care	\$804,654	0.2%	0.7%	0.23	0.5%	0.32	0.8%	0.21	0.5%	0.33
Bad Debt	\$1,987,695	0.4%	0.8%	0.50	0.8%	0.54	1.2%	0.36	1.0%	0.41
All Other	\$18,332,302	3.9%	3.1%	1.24	3.5%	1.10	2.2%	1.74	3.6%	1.07
Total Deductions	\$336,164,370	71.3%	67.9%	1.05	68.2%	1.05	69.2%	1.03	70.1%	1.02
Other Revenue & Net Gains of										
Other Revenue as % of Tota		4.0%	6.4%	0.63	3.6%	1.11	3.8%	1.05	4.0%	1.01
Net Gains/Losses as % of N	let Income	24.9%	11.1%	2.25	14.6%	1.70	15.2%	1.63	641.0%	0.04
Expenses as % of Total Expe	nses									
Salary/Fringe Benefits	\$31,250,701	24.5%	41.6%	0.59	43.1%	0.57	40.1%	0.61	24.7%	0.99
Supplies & Services	\$88,600,900	69.5%	52.7%	1.32	50.8%	1.37	54.4%	1.28	69.9%	1.00
Capital Component	\$7,562,687	5.9%	5.7%	1.03	6.2%	0.96	5.5%	1.08	5.4%	1.09
Fiscal Statistics	•									
Operating Margin (%)		9.5%	6.4%	1.48	10.1%	0.93	5.0%	1.90	5.8%	1.62
Total Hospital Net Income (9	%)	12.2%	7.1%	1.72	11.6%	1.05	5.8%	2.10	-1.2%	N/A
Return on Equity (%)	,	7.6%	3.1%	2.49	7.9%	0.96	2.3%	3.30	-0.7%	N/A
Current Ratio		1.6	2.9	0.57	6.2	0.26	2.8	0.58	1.4	1.13
Days in Net Patient Account	ts Receivable	49.4	85.9	0.57	54.4	0.91	86.5	0.57	49.4	1.00
Average Payment Period		50.0	125.5	0.40	44.2	1.13	128.9	0.39	51.2	0.98
Equity Financing (%)		84.2%	57.8%	1.46	79.9%	1.05	62.5%	1.35	81.7%	1.03
Long-Term Debt to Equity R	atio	0.1	0.4	0.19	0.1	0.51	0.3	0.25	0.1	0.82
Times Interest Earned		42.5	12.0	3.53	18.0	2.36	12.9	3.28	-7.2	N/A
Total Asset Turnover		0.6	0.4	1.42	0.7	0.91	0.4	1.54	0.7	0.91
Average Age of Plant (Years	s)	18.3	19.6	0.93	11.5	1.60	21.5	0.85	17.8	1.03
Increase (Decrease) Total N		-3.0%	3.9%	N/A	3.8%	N/A	0.2%	N/A	4.5%	N/A
Outpatient Gross Revenue	(% of Total GPR)	74.1%	67.6%	1.10	75.5%	0.98	74.2%	1.00	72.7%	1.02
Net Revenue Statistics	•									
Inpatient Net Revenue per [	Discharge	\$10,903	\$19,469	0.56	\$14,714	0.74	\$12,524	0.87	\$13,239	0.82
Inpatient Net Revenue per D		\$2,500	\$3,859	0.65	\$3,218	0.78	\$2,770	0.90	\$2,736	0.91
Outpatient Net Revenue per		\$1,126	\$875	1.29	\$732	1.54	\$766	1.47	\$1,134	0.99
Income Stat		:	•	sets		:		ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$471,209,953	Cash & Ca	sh Equivalents		\$1,038,730	Curre	nt Liabilities		\$16	5,709,776
Less Deductions	\$336,164,370		t Receivables		\$18,268,781	Long-	Term Debt			,660,083
Net Patient Revenue	\$135,045,583	Other Rece			\$585,732	. •	Liabilities			,256,205
Plus Other Revenue	\$5,672,440				,		total			6,626,064
Total Revenue	\$140,718,023	Land, Build	lings & Equipmen	nt (Net)	\$67,132,275	:			, , ,	
Less Expenses	\$127,414,288	Other Asse		` '	\$145,035,951	Unres	stricted Fund Ba	lance	\$195	,435,405
Non-Operating Gains/Losses	\$4,399,331	:					icted Fund Bala			\$0
Net Income	\$17,703,066	Total Asset	S		\$232,061,469		Liabilities & Fun		\$232	2,061,469
	, , , ,				, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,				,	, . ,

# 042 St Vincent Hospital

835 S Van Buren St Green Bay, WI 54301 920-433-0111

Fiscal Year: Type:

Control:

07/01 to 06/30 GMS

Religious Organization

General Medical & Surgical

County: Analysis Area:

Brown Northeastern (4)

/olume	Group:	

		All GMS Hospitals		Analysis	Area	Volume Group		FY 2023 vs	. 2022
				4		1			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	75.1%	61.5%	1.22	54.9%	1.37	75.8%	0.99	90.1%	0.83
Obstetrics	44.0%	41.1%	1.07	36.7%	0.29	51.5%	0.85	40.0%	1.10
Pediatrics	22.3%	67.0%	0.33	19.4%	1.15	55.6%	0.40	17.2%	1.30
Total Hospital	68.8%	61.6%	1.12	53.2%	1.29	70.4%	0.98	74.2%	0.93
Average Census (Patients)									
Adult Medical-Surgical	68.4	24.9	2.74	24.8	2.76	100.5	0.68	73.0	0.94
Obstetrics	10.6	5.0	2.11	4.3	2.44	13.4	0.79	10.0	1.05
Pediatrics	3.1	1.7	1.82	0.4	7.72	4.8	1.82	2.2	1.40
Total Hospital	154.1	44.9	3.43	44.4	3.47	190.9	0.81	153.5	1.00
Average Length of Stay (Days)									
Adult Medical-Surgical	4.5	4.5	0.99	4.0	1.11	4.8	0.93	5.0	0.91
Obstetrics	2.6	2.4	1.09	2.4	1.10	2.5	1.05	2.4	1.08
Pediatrics	3.4	3.8	0.89	2.9	1.14	4.2	0.81	2.9	1.15
Total Hospital	4.4	4.9	0.91	4.3	1.03	5.2	0.85	5.4	0.82
Surgical Operations									
Inpatient	2,397	989	2.42	829	2.89	3,644	0.66	2,542	0.94
Outpatient	5,870	4,208	1.40	6,019	0.98	11,922	0.49	5,212	1.13
Inpatient as % of All Surgeries	29.0%	19.0%	1.52	12.1%	2.40	23.4%	1.24	32.8%	0.88
Outpatient Visits									
Non-Emergency Visits	178,442	131,799	1.35	197,548	0.90	419,931	0.42	210,657	0.85
Emergency Visits	27,873	16,822	1.66	18,660	1.49	42,605	0.65	27,516	1.01
Full-Time Equivalents (FTEs)									
Administrators	42.2	17.5	2.41	19.4	2.17	59.1	0.71	56.3	0.75
Nurses, Licensed	468.4	232.9	2.01	276.2	1.70	886.0	0.53	495.8	0.94
Ancillary Nursing Personnel	78.2	42.6	1.83	44.0	1.78	175.9	0.44	84.7	0.92
All Other Personnel	613.4	453.0	1.35	479.5	1.28	1,728.4	0.35	659.0	0.93
Total FTEs	1,202.2	746.0	1.61	819.1	1.47	2,849.5	0.42	1,295.9	0.93
FTEs per 100 Patient Census (Adjusted)									
Administrators	9.0	12.3	0.73	10.2	0.88	11.2	0.80	14.8	0.60
Nurses, Licensed	99.5	163.8	0.61	144.4	0.69	167.8	0.59	130.7	0.76
Ancillary Nursing Personnel	16.6	30.0	0.55	23.0	0.72	33.3	0.50	22.3	0.74
All Other Personnel	130.3	318.6	0.41	250.7	0.52	327.4	0.40	173.7	0.75
Total FTEs	255.3	524.6	0.49	428.2	0.60	539.8	0.47	341.5	0.75
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	Nurserv:	

lotal Hospital:	
Beds Set Up & Staffed	224
Discharges	12,750
Inpatient Days	56,237

Contract with: Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

Yes

Yes

**Medicare-certified Swing Beds:** Average Beds Used Discharges Inpatient Days

**Newborn Nursery:** 24 0 **Bassinets** 0 1,415 **Total Births** 0 Newborn Days 2,217

# **042 St Vincent Hospital** Green Bay, WI 54301

Green Bay, Wi 54301		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	91	5,532	24,960	75.1%	68.4	4.5
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	1	13	299	4,513	95.1%	12.4	15.1
Hospice	4	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	1	14	339	1,141	22.3%	3.1	3.4
Obstetrics	1	24	1,464	3,851	44.0%	10.6	2.6
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	1	26	790	7,623	80.3%	20.9	9.6
Cardiac Intensive Unit	1	4	177	1,215	83.2%	3.3	6.9
Pediatric Intensive Care	1	10	546	1,781	48.8%	4.9	3.3
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	1	16	699	5,116	87.6%	14.0	7.3
Neonatal Intensive/Intermediate Care	1	26	272	6,037	63.6%	16.5	22.2
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	35	11	42.2	Surgical Personnel	20	22	32.0
Physicians & Dentists	1	0	1.0	Radiological Services Personnel	24	53	58.0
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	18	10	23.6
Dental Hygienists	0	0	0.0	Occupational Therapists	13	18	24.3
Registered Nurses	228	347	451.3	Occupational Therapy Assistants/Aides	0	2	1.5
Certified Nurse Midwives	0	0	0.0	Physical Therapists	58	31	78.4
Licensed Practical Nurses	3	2	4.3	Physical Therapy Assistants/Aides	9	9	13.7
Ancillary Nursing Personnel	17	119	78.2	Recreational Therapists	0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists	3	6	6.3
Nurse Practitioners	5	10	12.8	Psychologists	0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers	0	1	1.1
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals	61	47	89.9
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel	126	94	182.2
Pharmacy Personnel	23	23	33.7				
Clinical Laboratory Personnel	31	27	48.4		Total 680	858	1,202.2

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

### 042 St Vincent Hospital

23 vs. 2022 2 Ratio 6 0.99
6 0.99
6 1.05
6 1.00
6 0.98
6 1.00
6 1.07
6 1.00
6 0.21
6 0.70
6 0.97
6 1.00
1.17
0.07
0.87
1.06
1.09
6 4.53
6 N/A
6 N/A
7 1.60
3 1.16
0.74
6 1.05
1 0.82
1 0.02 1 N/A
1.01 3
5 1.03
6 1.13
6 1.00
1 001
) 1.21
\$43,119,344
\$34,386,125
\$3,666,760
\$81,172,229
\$632,286,490
\$0
\$713,458,719
\$

#### 043 Aurora Medical Center - Washington County

1032 East Sumner Street Hartford, WI 53027 262-673-2300

Fiscal Year: 01/01 to 12/31 Type:

Control:

GMS

General Medical & Surgical Other Not-For-Profit

County: Analysis Area: Washington Southeastern (2A)

Volume Group:

		All GMS Hospitals		Analysis	Area	Volume Group		FY 2023 vs.	. 2022
				2A		3			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	29.0%	61.5%	0.47	63.8%	0.45	32.8%	0.88	34.2%	0.85
Obstetrics	0.0%	41.1%	N/A	44.7%	N/A	18.9%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	32.5%	61.6%	0.53	63.4%	0.51	35.7%	0.91	37.5%	0.87
Average Census (Patients)									
Adult Medical-Surgical	8.4	24.9	0.34	22.9	0.37	5.6	1.50	9.9	0.85
Obstetrics	0.0	5.0	N/A	5.1	N/A	0.8	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	11.4	44.9	0.25	42.7	0.27	8.1	1.41	13.1	0.87
Average Length of Stay (Days)									
Adult Medical-Surgical	3.3	4.5	0.72	4.3	0.76	3.8	0.86	4.3	0.76
Obstetrics	0.0	2.4	N/A	2.3	N/A	2.1	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	3.5	4.9	0.71	4.5	0.77	3.8	0.91	4.4	0.79
Surgical Operations									
Inpatient	205	989	0.21	1,038	0.20	135	1.52	164	1.25
Outpatient	2,803	4,208	0.67	4,019	0.70	1,616	1.73	2,696	1.04
Inpatient as % of All Surgeries	6.8%	19.0%	0.36	20.5%	0.33	7.7%	0.89	5.7%	1.19
Outpatient Visits									
Non-Emergency Visits	86,443	131,799	0.66	117,094	0.74	55,406	1.56	79,517	1.09
Emergency Visits	9,899	16,822	0.59	18,746	0.53	8,784	1.13	9,551	1.04
Full-Time Equivalents (FTEs)									
Administrators	4.0	17.5	0.23	14.2	0.28	10.8	0.37	5.0	0.80
Nurses, Licensed	91.1	232.9	0.39	188.0	0.48	65.3	1.40	91.0	1.00
Ancillary Nursing Personnel	21.8	42.6	0.51	37.4	0.58	8.4	2.58	22.0	0.99
All Other Personnel	180.4	453.0	0.40	333.2	0.54	151.7	1.19	168.3	1.07
Total FTEs	297.3	746.0	0.40	572.8	0.52	236.3	1.26	286.3	1.04
FTEs per 100 Patient Census (Adjusted)									
Administrators	5.9	12.3	0.48	10.1	0.58	21.5	0.27	6.5	0.90
Nurses, Licensed	133.8	163.8	0.82	134.3	1.00	129.7	1.03	118.7	1.13
Ancillary Nursing Personnel	32.0	30.0	1.07	26.7	1.20	16.8	1.91	28.7	1.11
All Other Personnel	265.0	318.6	0.83	238.0	1.11	301.4	0.88	219.5	1.21
Total FTEs	436.7	524.6	0.83	409.2	1.07	469.3	0.93	373.3	1.17
Total Hospital:	Contract with:	<u> </u>	Medi	care-certified S	wing Beds:		Newborn	Nursery:	

Beds Set Up & Staffed 35 Discharges 1,200 Inpatient Days 4,157

Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

Yes Yes Average Beds Used Discharges Inpatient Days

0 0 Bassinets **Total Births** 0 0 0 Newborn Days 0

# 043 Aurora Medical Center - Washington County

Hartford, WI 53027

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	29	938	3,070	29.0%	8.4	3.3
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	6	266	1,087	49.6%	3.0	4.1
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	3_	0	0_	0_	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	4	0	4.0	Surgical Personnel		10	1	10.8
Physicians & Dentists	10	13	12.4	Radiological Services Personnel		16	11	20.6
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		4	2	4.7
Dental Hygienists	0	0	0.0	Occupational Therapists		1	2	2.3
Registered Nurses	46	67	81.5	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		1	1	1.6
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		1	2	2.3
Ancillary Nursing Personnel	6	34	21.8	Recreational Therapists		0	0	0.0
Physician Assistants	0	2	0.9	Dietitians & Nutritionists		1	0	1.0
Nurse Practitioners	1	3	2.9	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	5	2	5.6	Social Workers		0	3	1.8
Clinical Nurse Specialists	1	0	1.0	All Other Health Professionals		13	10	19.3
Health Info Mgmt-Administrators/Technicians	1	4	3.4	All Other Personnel		50	41	69.8
Pharmacy Personnel	5	3	5.6					
Clinical Laboratory Personnel	13	4	15.5		Total	195	211	297.3

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 043 Aurora Medical Center - Washington County

Hartford, WI 53027			All GMS Ho	spitals	Analysis Are	a	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	2A Value	Ratio	3 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total (	Gross Patient Revenue									
Medicare	\$154,159,876	52.2%	48.2%	1.08	53.0%	0.98	50.4%	1.03	50.2%	1.04
Medical Assistance	\$24,543,994	8.3%	14.2%	0.58	11.4%	0.73	11.9%	0.70	8.8%	0.94
Commercial	\$105,074,070	35.5%	32.4%	1.10	32.8%	1.08	34.9%	1.02	37.4%	0.95
All Other	\$11,827,102	4.0%	5.2%	0.77	2.8%	1.43	2.7%	1.46	3.6%	1.11
Deductions as % of Total Gros	ss Patient Revenue									
Medicare	\$127,776,430	43.2%	37.1%	1.17	43.5%	0.99	34.8%	1.24	41.3%	1.05
Medical Assistance	\$21,822,442	7.4%	11.2%	0.66	9.4%	0.79	8.4%	0.88	7.8%	0.95
Commercial	\$55,780,643	18.9%	14.9%	1.26	15.9%	1.19	13.4%	1.41	19.5%	0.97
Charity Care	\$1,603,833	0.5%	0.7%	0.74	0.8%	0.66	0.7%	0.79	0.6%	0.86
Bad Debt	\$2,691,432	0.9%	0.8%	1.07	0.9%	1.02	1.0%	0.95	0.9%	1.00
All Other	\$5,158,167	1.7%	3.1%	0.56	1.8%	1.00	1.9%	0.94	1.9%	0.94
Total Deductions	\$214,832,947	72.7%	67.9%	1.07	72.2%	1.01	60.1%	1.21	71.9%	1.01
Other Revenue & Net Gains or										
Other Revenue as % of Total		1.0%	6.4%	0.15	4.3%	0.23	3.7%	0.26	0.3%	2.83
Net Gains/Losses as % of Net	et Income	0.1%	11.1%	0.01	N/A	N/A	21.8%	0.00	N/A	N/A
Expenses as % of Total Expen	ises									
Salary/Fringe Benefits	\$28,021,458	44.8%	41.6%	1.08	38.8%	1.16	46.1%	0.97	45.7%	0.98
Supplies & Services	\$30,570,533	48.8%	52.7%	0.93	53.3%	0.92	46.6%	1.05	47.6%	1.03
Capital Component	\$3,993,178	6.4%	5.7%	1.11	7.9%	0.81	7.3%	0.88	6.6%	0.97
Fiscal Statistics										
Operating Margin (%)		23.3%	6.4%	3.65	9.2%	2.54	8.5%	2.72	20.3%	1.15
Total Hospital Net Income (%	6)	23.3%	7.1%	3.28	8.1%	2.86	10.7%	2.18	20.2%	1.15
Return on Equity (%)	-,	8.6%	3.1%	2.81	4.9%	1.76	2.9%	2.99	7.3%	1.18
Current Ratio		38.0	2.9	13.22	12.4	3.07	1.7	22.06	30.4	1.25
Days in Net Patient Accounts	s Receivable	56.0	85.9	0.65	50.4	1.11	136.5	0.41	59.0	0.95
Average Payment Period		31.7	125.5	0.25	31.3	1.01	286.0	0.11	39.5	0.80
Equity Financing (%)		96.4%	57.8%	1.67	85.9%	1.12	49.5%	1.95	93.5%	1.03
Long-Term Debt to Equity Ra	atio	0.0	0.4	N/A	0.1	N/A	0.6	N/A	0.0	N/A
Times Interest Earned		51.8	12.0	4.30	8.8	5.86	15.7	3.31	39.3	1.32
Total Asset Turnover		0.4	0.4	0.86	0.6	0.61	0.3	1.40	0.4	1.02
Average Age of Plant (Years	)	11.9	19.6	0.61	11.9	1.00	26.1	0.46	12.1	0.98
Increase (Decrease) Total No		8.1%	3.9%	2.06	0.8%	9.75	9.7%	0.84	-0.2%	N/A
Outpatient Gross Revenue (		83.3%	67.6%	1.23	68.7%	1.21	84.3%	0.99	82.3%	1.01
Net Revenue Statistics										
Inpatient Net Revenue per D	ischarge	\$13,975	\$19,469	0.72	\$14,690	0.95	\$14,823	0.94	\$15,034	0.93
Inpatient Net Revenue per D		\$4,031	\$3,859	1.04	\$3,206	1.26	\$3,524	1.14	\$3,295	1.22
Outpatient Net Revenue per		\$692	\$875	0.79	\$746	0.93	\$832	0.83	\$682	1.01
Income State		;		sets	ψσ	;	•		d Balances	
Gross Patient Revenue (GPR)	\$295,605,040	Cash & Ca	sh Equivalents	55615	\$183,233,052	Curre	ent Liabilities	ties & i uii		5,210,423
Less Deductions	\$214,832,947		Receivables		\$12,386,658		-Term Debt		Ψ	\$0
Net Patient Revenue	\$80,772,093	Other Rece			\$8,809		· Liabilities		¢.	2,717,167
Plus Other Revenue	\$792,448	: Other rece	ervables		Ψ0,009		ototal			7,927,590
Total Revenue	\$81,564,541	Land Ruile	lings & Equipmer	nt (Net)	\$19,734,918	Sur	notal .		Ф1	,321,330
Less Expenses	\$62,585,169	Other Asse		it (140t)	\$5,408,203	Unros	stricted Fund Ba	lance	¢210	2,844,050
Non-Operating Gains/Losses	\$16,418	Culci Asse	10		ψυ, <del>4</del> υυ,2υ3		icted Fund Bala		φ2 12	2,044,030
Net Income		Total Asset	c		\$220,771,640		Liabilities & Fun		დეეი	ەھ 771,640,
NET HICOIDE	\$18,995,790	Total Asset	5		φ220,111,040	Total	LIADIIIII <del>US</del> & FUN	u Dalance	\$220	),111,0 <del>4</del> 0

# 044 Tamarack Health Hayward Medical Center

11040 N State Road 77 Hayward, WI 54843 715-934-4321

Fiscal Year: 04/01 to 03/31

Type: GMS

Control:

Critical Access Hospital Other Not-For-Profit

County: Sawyer

Analysis Area: Western Lake Superior (7)

Volume Group:

		All GMS Ho	ospitals	Analysis 7	Area	Volume G	roup	FY 2023 vs	. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	, Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	36.0%	61.5%	0.59	31.6%	1.14	32.8%	1.10	35.0%	1.03
Obstetrics	17.9%	41.1%	0.44	23.2%	0.03	18.9%	0.95	19.3%	0.93
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	33.1%	61.6%	0.54	33.6%	0.99	35.7%	0.93	32.5%	1.02
Average Census (Patients)									
Adult Medical-Surgical	7.6	24.9	0.30	6.2	1.21	5.6	1.35	7.4	1.03
Obstetrics	0.7	5.0	0.14	1.0	0.69	8.0	0.87	0.8	0.93
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	8.3	44.9	0.18	7.7	1.07	8.1	1.03	8.1	1.02
Average Length of Stay (Days)									
Adult Medical-Surgical	3.9	4.5	0.85	4.5	0.86	3.8	1.02	4.1	0.93
Obstetrics	2.2	2.4	0.92	2.2	0.99	2.1	1.06	2.1	1.06
Pediatrics	0.0	3.8	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	3.6	4.9	0.75	4.7	0.77	3.8	0.95	3.8	0.96
Surgical Operations									
Inpatient	97	989	0.10	53	1.84	135	0.72	96	1.01
Outpatient	1,042	4,208	0.25	1,137	0.92	1,616	0.64	998	1.04
Inpatient as % of All Surgeries	8.5%	19.0%	0.45	4.4%	1.92	7.7%	1.11	8.8%	0.97
Outpatient Visits									
Non-Emergency Visits	38,805	131,799	0.29	38,279	1.01	55,406	0.70	32,730	1.19
Emergency Visits	9,035	16,822	0.54	7,241	1.25	8,784	1.03	8,993	1.00
Full-Time Equivalents (FTEs)									
Administrators	4.0	17.5	0.23	2.3	1.71	10.8	0.37	4.0	1.00
Nurses, Licensed	76.2	232.9	0.33	73.5	1.04	65.3	1.17	64.5	1.18
Ancillary Nursing Personnel	14.8	42.6	0.35	11.3	1.31	8.4	1.76	9.9	1.50
All Other Personnel	234.6	453.0	0.52	164.2	1.43	151.7	1.55	198.8	1.18
Total FTEs	329.6	746.0	0.44	251.4	1.31	236.3	1.40	277.2	1.19
FTEs per 100 Patient Census (Adjusted)									
Administrators	7.7	12.3	0.63	3.5	2.18	21.5	0.36	8.9	0.87
Nurses, Licensed	147.2	163.8	0.90	111.2	1.32	129.7	1.14	143.7	1.02
Ancillary Nursing Personnel	28.7	30.0	0.96	17.1	1.67	16.8	1.71	22.1	1.30
All Other Personnel	453.5	318.6	1.42	248.5	1.83	301.4	1.50	442.6	1.02
Total FTEs	637.1	524.6	1.21	380.3	1.68	469.3	1.36	617.3	1.03
Total Hospital:	Contract with:		Medicare-o		care-certified Swing Beds:		Newborn		

Beds Set Up & Staffed 25 Discharges . 833 Inpatient Days 3,024

Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

No

No

Average Beds Used Discharges Inpatient Days

2 Bassinets 64 **Total Births** 116 811 Newborn Days 223

6

# 044 Tamarack Health Hayward Medical Center

Hayward, WI 54843

•	l aval af	Beds Set Up & Staffed	Diagharras 0	Dationt Davis	0	Average Census	Average Length of Stay
Inpatient Service Area	Level of Service*	03/31/2023	Discharges & Transfers**	Patient Days of Care	Occupancy Rate (%)	(Patients)	(Days)
General Medical-Surgical					,	,	` ,
Adult Medical-Surgical, Acute	1	21	715	2,762	36.0%	7.6	3.9
Orthopedic	5	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	5	0	0	0	0.0%	0.0	0.0
Hospice	5	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	5	0	0	0	0.0%	0.0	0.0
Obstetrics	1	4	118	262	17.9%	0.7	2.2
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	5	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	4	0	4.0	Surgical Personnel		3	0	3.0
Physicians & Dentists	14	5	16.1	Radiological Services Personnel		11	11	15.5
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		1	3	2.8
Dental Hygienists	0	0	0.0	Occupational Therapists		2	2	3.5
Registered Nurses	45	44	66.7	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		5	6	8.2
Licensed Practical Nurses	0	1	0.9	Physical Therapy Assistants/Aides		2	0	2.0
Ancillary Nursing Personnel	5	23	14.8	Recreational Therapists		0	0	0.0
Physician Assistants	1	4	3.5	Dietitians & Nutritionists		1	0	1.0
Nurse Practitioners	1	4	3.8	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	4	1	4.8	Social Workers		3	0	3.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		34	15	39.2
Health Info Mgmt-Administrators/Technicians	7	1	7.9	All Other Personnel		78	50	106.8
Pharmacy Personnel	5	0	5.0					
Clinical Laboratory Personnel	7	2	8.0		Total	237	180	329.6

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 044 Tamarack Health Hayward Medical Center

<b>044 Tamarack Health Hayward</b> I Hayward, WI 54843			All GMS Ho	spitals	Analysis Are	ea	Volume G	roup	FY 2023 vs	s. 2022
0.1.4.15		E) / 0000	,,,	5 "	7	<b>5</b> .:	3	<b>5</b> "	F) / 0000	<b>5</b> "
Selected Financial Statistics  Gross Revenue as % of Total	Cross Batiant Bayanua	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Medicare	\$72,573,508;	50.5%	48.2%	1.05	52.4%	0.96	50.4%	1.00	49.0%	1.03
Medical Assistance	\$26,757,074;	18.6%	14.2%	1.31	16.1%	1.15	11.9%	1.56	19.3%	0.97
Commercial	\$31,995,553 <b>:</b>	22.3%	32.4%	0.69	25.8%	0.86	34.9%	0.64	22.8%	0.97
All Other	\$12,473,322;	22.3 <i>%</i> 8.7%	5.2%	1.66	5.6%	1.55	2.7%	3.16	8.9%	0.97
Deductions as % of Total Gro		0.770	3.270	1.00	3.0%	1.55	<del>2</del> .7.70	3.10	0.970	0.97
Medicare	\$39.483.677	27.5%	37.1%	0.74	28.7%	0.96	34.8%	0.79	27.2%	1.01
Medical Assistance	\$17,010,265	11.8%	11.2%	1.06	11.1%	1.07	8.4%	1.40	12.9%	0.91
Commercial	\$5,757,265	4.0%	14.9%	0.27	5.9%	0.68	13.4%	0.30	3.2%	1.26
Charity Care	\$603,845;	0.4%	0.7%	0.27	0.4%	1.04	0.7%	0.30	0.7%	0.58
Bad Debt	\$2,623,168;	1.8%	0.7%	2.15	1.5%	1.22	1.0%	1.90	1.1%	1.65
		3.4%		1.09	2.7%		1.9%		4.2%	
All Other	\$4,920,675		3.1%			1.28 0.97		1.85		0.82
Total Deductions	\$70,398,895	49.0%	67.9%	0.72	50.3%	0.97	60.1%	0.82	49.3%	0.99
Other Revenue & Net Gains o		0.00/	0.40/	0.04	4.50/	0.40	2.70/	0.00	0.20/	0.70
Other Revenue as % of Tota		0.2%	6.4%	0.04	1.5%	0.16	3.7%	0.06	0.3%	0.76
Net Gains/Losses as % of N		N/A	11.1%	N/A	27.6%	N/A	21.8%	N/A	29.3%	N/A
Expenses as % of Total Expenses		E7 E0/	44.00/	4.00	40.70/	4.40	40.40/	4.05	E0 00/	0.07
Salary/Fringe Benefits	\$39,098,233	57.5%	41.6%	1.38	49.7%	1.16	46.1%	1.25	59.2%	0.97
Supplies & Services	\$21,690,662	31.9%	52.7%	0.61	43.4%	0.73	46.6%	0.68	31.3%	1.02
Capital Component	\$7,224,790:	10.6%	5.7%	1.85	6.9%	1.54	7.3%	1.46	9.5%	1.12
Fiscal Statistics		7.00/	0.40/	4.40	0.00/	0.70	0.50/	0.00	0.00/	4 44
Operating Margin (%)	<b></b>	7.6%	6.4%	1.19	9.6%	0.79	8.5%	0.88	6.8%	1.11
Total Hospital Net Income (9	<b>6</b> )	7.3%	7.1%	1.03	12.8%	0.57	10.7%	0.68	9.3%	0.78
Return on Equity (%)		4.7%	3.1%	1.55	1.6%	2.97	2.9%	1.64	5.7%	0.84
Current Ratio		7.4	2.9	2.57	1.3	5.50	1.7	4.29	5.1	1.45
Days in Net Patient Account	s Receivable	46.5	85.9	0.54	276.9	0.17	136.5	0.34	44.0	1.06
Average Payment Period		44.3	125.5	0.35	717.7	0.06	286.0	0.15	67.4	0.66
Equity Financing (%)		86.0%	57.8%	1.49	40.6%	2.12	49.5%	1.74	81.8%	1.05
Long-Term Debt to Equity R	atio	0.1	0.4	0.22	0.9	0.10	0.6	0.13	0.1	0.79
Times Interest Earned		20.8	12.0	1.73	29.2	0.71	15.7	1.33	55.3	0.38
Total Asset Turnover		0.7	0.4	1.52	0.1	5.40	0.3	2.47	0.6	1.10
Average Age of Plant (Years		7.0	19.6	0.36	54.5	0.13	26.1	0.27	8.9	0.79
Increase (Decrease) Total N		11.2%	3.9%	2.83	7.7%	1.45	9.7%	1.15	12.3%	0.90
Outpatient Gross Revenue (	% of Total GPR)	84.0%	67.6%	1.24	88.6%	0.95	84.3%	1.00	81.9%	1.03
Net Revenue Statistics										
Inpatient Net Revenue per D		\$21,630	\$19,469	1.11	\$17,278	1.25	\$14,823	1.46	\$21,899	0.99
Inpatient Net Revenue per D		\$5,022	\$3,859	1.30	\$3,301	1.52	\$3,524	1.43	\$4,943	1.02
Outpatient Net Revenue per	Visit	\$1,183	\$875	1.35	\$1,111	1.06	\$832	1.42	\$1,179	1.00
Income State	ement	:	As	sets	•	:	Liabil	ities & Fun	d Balances	
Gross Patient Revenue (GPR)	\$143,799,457	Cash & Ca	sh Equivalents		\$42,366,013	Curre	nt Liabilities		\$7	7,615,380
Less Deductions	\$70,398,895	Net Patien	t Receivables		\$9,351,527	: Long-	-Term Debt		\$8	3,183,811
Net Patient Revenue	\$73,400,562	Other Rece	eivables		\$606,129		Liabilities			\$0
Plus Other Revenue	\$175,765					Sub	ototal		\$15	5,799,191
Total Revenue	\$73,576,327	Land, Build	lings & Equipmer	nt (Net)	\$45,363,377					
Less Expenses	\$68,013,685	Other Asse		. ,	\$15,251,861	Unres	stricted Fund Ba	alance	\$97	,139,715
Non-Operating Gains/Losses	-\$211,161						icted Fund Bala		•	\$0
Net Income	\$5,351,481	Total Asset	s		\$112,938,907		Liabilities & Fur		\$112	2,938,906
	. , , -				. , ,				•	

# 045 Gundersen St. Joseph's Hospital and Clinics

509

Organization (PPO)

Yes

Preferred Provider

PO Box 527, 400 Water Avenue

Hillsboro, WI 54634

608-489-8000

Inpatient Days

Fiscal Year: 10/01 to 9/30

Type: GMS

Control:

Critical Access Hospital Other Not-For-Profit

County: Analysis Area:

Vernon Southwestern (5B)

Volume Group: 2

1,325

Newborn Days

0

		All GMS Ho	ospitals	Analysis 5B	Area	Volume G 2	roup	FY 2023 vs	s. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	10.7%	61.5%	0.17	47.2%	0.23	19.5%	0.55	14.6%	0.74
Obstetrics	0.0%	41.1%	N/A	53.6%	N/A	12.6%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	32.3%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	10.7%	61.6%	0.17	51.9%	0.21	19.6%	0.55	14.6%	0.74
Average Census (Patients)									
Adult Medical-Surgical	1.4	24.9	0.06	17.2	0.08	2.6	0.54	1.9	0.74
Obstetrics	0.0	5.0	N/A	4.4	N/A	0.5	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	0.6	N/A	0.0	N/A	0.0	N/A
Total Hospital	1.4	44.9	0.03	28.6	0.05	2.9	0.48	1.9	0.74
Average Length of Stay (Days)									
Adult Medical-Surgical	3.7	4.5	0.82	3.7	1.02	3.6	1.03	4.1	0.92
Obstetrics	0.0	2.4	N/A	2.0	N/A	1.8	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	2.4	N/A	0.0	N/A	0.0	N/A
Total Hospital	3.7	4.9	0.77	4.2	0.89	3.2	1.16	4.1	0.92
Surgical Operations					0.00				
Inpatient	4	989	0.00	840	0.00	169	0.02	2	2.00
Outpatient	160	4,208	0.04	3,492	0.05	1,744	0.09	157	1.02
Inpatient as % of All Surgeries	2.4%	19.0%	0.13	19.4%	0.13	8.9%	0.28	1.3%	1.94
Outpatient Visits					0.00	00.500			
Non-Emergency Visits	39,312	131,799	0.30	137,645	0.29 0.15	28,500	1.38	40,240	0.98
Emergency Visits	2,363	16,822	0.14	15,585	0.15	5,439	0.43	2,927	0.81
Full-Time Equivalents (FTEs)				40.0	4.04	5.0			
Administrators	17.0	17.5	0.97	13.0	1.31 0.25	5.9	2.89	14.0	1.21
Nurses, Licensed	38.9	232.9	0.17	152.9	0.23	39.4	0.99	35.6	1.09
Ancillary Nursing Personnel	6.5	42.6	0.15	23.1	0.26	6.0 78.1	1.09	6.2	1.05
All Other Personnel	100.5	453.0	0.22	424.9	0.24	129.4	1.29	94.5	1.06
Total FTEs	162.8	746.0	0.22	613.9	0.27	129.4	1.26	150.2	1.08
FTEs per 100 Patient Census (Adjuste Administrators	ed) 99.4	12.3	8.08	7.6	13.11	29.9	3.33	55.2	1.80
	227.3		1.39	7.6 89.3	2.54	29.9 199.9	3.33 1.14	55.2 140.3	1.62
Nurses, Licensed	38.0	163.8 30.0	1.39	13.5	2.5 <del>4</del> 2.81	30.4	1.1 <del>4</del> 1.25	140.3 24.4	1.62
Ancillary Nursing Personnel All Other Personnel	587.3	30.0 318.6	1.27	248.3	2.01	30.4 396.6	1.25 1.48	24.4 372.9	1.58
Total FTEs	952.0	516.6 524.6	1.6 <del>4</del> 1.81	246.3 358.8	2.65	656.8	1.46 1.45	592.8	1.56
		524.0							1.01
<b>Total Hospital:</b> Beds Set Up & Staffed 13	Contract with:			care-certified S			<b>Newborn</b> Bassi	Nursery:	0
•		Voo		verage Beds Us	eu	9 112	Bassi Total		0
Discharges 136	Organization (HMC	J)		ischarges		112		BIRINS	0

Inpatient Days

# 045 Gundersen St. Joseph's Hospital and Clinics

Hillsboro, WI 54634

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	9/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	13	136	509	10.7%	1.4	3.7
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	3	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	3	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Numbe	r Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Tim	ne Part-Time	FTE
Administrators/Assistant Administrators	17	0	17.0	Surgical Personnel	1	1	1.8
Physicians & Dentists	1	0	1.0	Radiological Services Personnel	5	1	5.0
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	1	0	1.0
Dental Hygienists	0	0	0.0	Occupational Therapists	2	1	2.0
Registered Nurses	23	35	36.9	Occupational Therapy Assistants/Aides	0	3	0.7
Certified Nurse Midwives	1	0	1.0	Physical Therapists	2	2	3.8
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides	2	0	2.0
Ancillary Nursing Personnel	4	12	6.5	Recreational Therapists	0	0	0.0
Physician Assistants	5	0	5.0	Dietitians & Nutritionists	0	0	0.0
Nurse Practitioners	1	0	1.0	Psychologists	3	1	3.8
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers	1	0	1.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals	2	2	3.2
Health Info Mgmt-Administrators/Technicians	2	4	4.9	All Other Personnel	40	13	45.2
Pharmacy Personnel	0	5	2.2				
Clinical Laboratory Personnel	4	1	4.5		Total 127	85	162.8

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 045 Gundersen St. Joseph's Hospital and Clinics

Hillsboro, WI 54634			All GMS Ho	spitals	Analysis Are	a	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	5B Value	Ratio	2 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue	1 1 2020	Varac	ratio	Value	rtatio	Value	ratio	112022	rtatio
Medicare	\$36,058,498	49.1%	48.2%	1.02	47.0%	1.05	47.8%	1.03	48.1%	1.02
Medical Assistance	\$10,190,736	13.9%	14.2%	0.98	10.2%	1.36	12.9%	1.08	14.3%	0.97
Commercial	\$21,463,530	29.2%	32.4%	0.90	34.4%	0.85	35.2%	0.83	28.1%	1.04
All Other	\$5,701,108	7.8%	5.2%	1.49	8.4%	0.92	4.2%	1.85	9.5%	0.81
Deductions as % of Total Gro										
Medicare	\$14,871,912	20.3%	37.1%	0.55	34.0%	0.60	28.9%	0.70	18.4%	1.10
Medical Assistance	\$5,930,656	8.1%	11.2%	0.72	8.1%	0.99	8.0%	1.00	9.3%	0.87
Commercial	\$10,834,490	14.8%	14.9%	0.99	15.7%	0.94	13.7%	1.08	12.5%	1.18
Charity Care	\$1,977,797	2.7%	0.7%	3.69	1.1%	2.48	0.6%	4.76	1.4%	1.93
Bad Debt	\$1,317,843	1.8%	0.8%	2.12	0.9%	1.99	0.8%	2.18	2.3%	0.77
All Other	\$1,822,173	2.5%	3.1%	0.79	6.3%	0.39	5.2%	0.48	4.7%	0.53
Total Deductions	\$36,754,871	50.1%	67.9%	0.74	66.1%	0.76	57.3%	0.87	48.6%	1.03
Other Revenue & Net Gains of	• • • • • • • • • • • • • • • • • • • •	99								!!
Other Revenue as % of Total		13.7%	6.4%	2.13	22.5%	0.61	2.9%	4.64	5.7%	2.39
Net Gains/Losses as % of N		2.4%	11.1%	0.22	110.0%	0.02	7.9%	0.31	N/A	N/A
Expenses as % of Total Expe										! *///
Salary/Fringe Benefits	\$15,587,534	45.1%	41.6%	1.08	54.1%	0.83	41.9%	1.08	46.1%	0.98
Supplies & Services	\$15,404,772	44.6%	52.7%	0.85	41.9%	1.06	51.7%	0.86	42.3%	1.05
Capital Component	\$3,584,628	10.4%	5.7%	1.80	4.0%	2.60	6.4%	1.62	11.6%	0.89
Fiscal Statistics	ψυ,υο4,υ201	10.470			4.070	. 4.00	0.470	!.04	! !	0.03
Operating Margin (%)		18.6%	6.4%	2.92	-0.2%	N/A	12.9%	1.44	14.4%	1.29
Total Hospital Net Income (	0/.)	18.9%	7.1%	2.67	2.0%	9.47	13.9%	1.44	14.4%	1.32
Return on Equity (%)	76)	12.2%	3.1%	3.99	1.6%	7.55	1.2%	10.43	8.4%	1.45
Current Ratio		9.8	2.9	3.41	31.1	0.31	1.2%	9.85	9.9	0.99
Days in Net Patient Account	ta Bassiyahla	9.6 47.7	85.9	0.56	60.3	0.79	442.3	0.11	49.2	0.98
	is Receivable	36.0	125.5	0.30	10.3	3.50				
Average Payment Period					87.7%	0.70	1183.6	0.03	35.0	1.03
Equity Financing (%)	)_4;_	61.2%	57.8%	1.06			33.2%	1.84	57.4%	1.07
Long-Term Debt to Equity R	talio	0.6	0.4	1.42	0.1	9.95	1.2	0.48	0.7	0.83
Times Interest Earned		11.4	12.0	0.95	12.7	0.90	46.5	0.25	7.3	1.55
Total Asset Turnover	- \	0.6	0.4	1.50	0.8	0.81	0.1	7.68	0.6	1.10
Average Age of Plant (Years		4.2	19.6	0.21	10.0	0.42	99.6	0.04	3.6	1.16
Increase (Decrease) Total N		10.7%	3.9%	2.70	-2.2%	N/A	20.1%	0.53	6.4%	1.67
Outpatient Gross Revenue	(% of lotal GPR)	92.0%	67.6%	1.36	82.8%	1.11	85.5%	1.08	92.5%	0.99
Net Revenue Statistics	D: 1	000 054	<b>#40.400</b>	4.05	040.000	4.00	<b>#</b> 40.070	4.55	<b>#00.000</b>	4.00
Inpatient Net Revenue per I	•	\$26,254	\$19,469	1.35	\$19,060	1.38	\$16,973	1.55	\$20,280	1.29
Inpatient Net Revenue per I		\$3,489	\$3,859	0.90	\$4,078	0.86	\$3,576	0.98	\$3,140	1.11
Outpatient Net Revenue pe	r Visit	\$748	\$875	0.86	\$880	0.85	\$948	0.79	\$683	1.09
Income Stat				sets			Liabili	ities & Fun	d Balances	
Gross Patient Revenue (GPR)	\$73,413,873		sh Equivalents		\$24,838,852		nt Liabilities			3,155,718
Less Deductions	\$36,754,871		t Receivables		\$4,789,826	, •	Term Debt		\$22	2,505,608
Net Patient Revenue	\$36,659,002	Other Rece	eivables		\$526,208		Liabilities			\$30
Plus Other Revenue	\$5,800,832					Sub	total		\$25	5,661,356
Total Revenue	\$42,459,835		lings & Equipmer	nt (Net)	\$34,328,763	:				
Less Expenses	\$34,576,934	Other Asse	ets		\$1,669,710	Unres	stricted Fund Ba	alance	\$40	0,492,003
Non-Operating Gains/Losses	\$196,529	:				Restr	icted Fund Bala	nce		\$0
Net Income	\$8,079,430	Total Asset	S		\$66,153,359	Total	Liabilities & Fur	nd Balance	\$66	5,153,359

### 046 Hudson Hospital & Clinics

405 Stageline Road Hudson, WI 54016 715-531-6000

Fiscal Year: Type:

01/01 to 12/31 GMS

County: Analysis Area: Saint Croix West Central (5A)

Volume Group:

Control:

Other Not-For-Profit

Critical Access Hospital

/ 15-531-6000		Contro	oi. O	ther Not-For-Pro	JIIL					
		All GMS Hospitals		Analysis Area		Volume Group		FY 2023 vs. 2022		
				5A		5				
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio	
Occupancy Rate (%)										
Adult Medical-Surgical	39.5%	61.5%	0.64	56.8%	0.70	54.8%	0.72	40.2%	0.98	
Obstetrics	38.5%	41.1%	0.94	34.7%	0.08	34.5%	1.12	41.4%	0.93	
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	0.0%	N/A	0.0%	N/A	
Total Hospital	39.2%	61.6%	0.64	54.3%	0.72	59.6%	0.66	40.5%	0.97	
Average Census (Patients)										
Adult Medical-Surgical	6.7	24.9	0.27	12.6	0.53	15.8	0.42	6.8	0.98	
Obstetrics	2.7	5.0	0.54	2.6	1.03	2.9	0.92	2.9	0.93	
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.0	N/A	0.0	N/A	
Total Hospital	9.4	44.9	0.21	18.5	0.51	29.6	0.32	9.7	0.97	
Average Length of Stay (Days)										
Adult Medical-Surgical	3.1	4.5	0.67	4.3	0.71	4.2	0.74	3.3	0.92	
Obstetrics	1.9	2.4	0.80	2.3	0.85	2.3	0.84	1.9	1.00	
Pediatrics	0.0	3.8	N/A	0.0	N/A	0.0	N/A	0.0	N/A	
Total Hospital	2.6	4.9	0.54	4.4	0.59	4.4	0.60	2.7	0.96	
Surgical Operations										
Inpatient	169	989	0.17	358	0.47	409	0.41	193	0.88	
Outpatient	1,710	4,208	0.41	2,715	0.63	2,735	0.63	1,540	1.11	
Inpatient as % of All Surgeries	9.0%	19.0%	0.47	11.6%	0.77	13.0%	0.69	11.1%	0.81	
Outpatient Visits										
Non-Emergency Visits	33,373	131,799	0.25	80,185	0.42	92,528	0.36	39,810	0.84	
Emergency Visits	11,202	16,822	0.67	8,854	1.27	17,976	0.62	10,810	1.04	
Full-Time Equivalents (FTEs)										
Administrators	13.0	17.5	0.74	10.4	1.25	12.7	1.02	14.7	0.89	
Nurses, Licensed	79.9	232.9	0.34	132.4	0.60	137.2	0.58	83.6	0.96	
Ancillary Nursing Personnel	14.7	42.6	0.35	20.9	0.70	29.9	0.49	11.7	1.26	
All Other Personnel	175.1	453.0	0.39	273.9	0.64	239.1	0.73	169.3	1.03	
Total FTEs	282.7	746.0	0.38	437.6	0.65	418.9	0.67	279.3	1.01	
FTEs per 100 Patient Census (Adjusted										
Administrators	23.3	12.3	1.89	13.2	1.77	10.9	2.13	26.7	0.87	
Nurses, Licensed	143.1	163.8	0.87	167.9	0.85	117.7	1.22	152.0	0.94	
Ancillary Nursing Personnel	26.4	30.0	0.88	26.5	0.99	25.6	1.03	21.2	1.24	
All Other Personnel	313.5	318.6	0.98	347.5	0.90	205.0	1.53	307.9	1.02	
Total FTEs	506.2	524.6	0.96	555.1	0.91	359.2	1.41	507.8	1.00	
Total Hospital:	Contract with:		Medi	care-certified Sv	wing Beds:		Newborn	Nursery:		
Beds Set Up & Staffed 24	Health Maintenance			verage Beds Us		3		Bassinets		
Discharges 1,311	Organization (HMO	) Yes	D	ischarges		75	Total E	Births	508	

Discharges 1,311 Inpatient Days 3,434

Organization (HMO) Preferred Provider Organization (PPO)

Yes

Discharges Inpatient Days

75 Total Births 508 1,162 Newborn Days 897

# 046 Hudson Hospital & Clinics

Hudson, WI 54016

		Beds Set Up				Average	Average	
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay	
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)	
General Medical-Surgical								
Adult Medical-Surgical, Acute	1	17	802	2,450	39.5%	6.7	3.1	
Orthopedic	2	0	0	0	0.0%	0.0	0.0	
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0	
Hospice	2	0	0	0	0.0%	0.0	0.0	
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0	
Other Acute	3	0	0	0	0.0%	0.0	0.0	
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0	
Obstetrics	1	7	507	984	38.5%	2.7	1.9	
Psychiatric	3	0	0	0	0.0%	0.0	0.0	
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0	
ICU/CCU								
Medical-Surgical Intensive Care	3	0	0	0	0.0%	0.0	0.0	
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0	
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0	
Burn Care	3	0	0	0	0.0%	0.0	0.0	
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0	
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0	
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0	
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0	
Subacute care	3	0	0	0	0.0%	0.0	0.0	
Other inpatient	3	0	0	0	0.0%	0.0	0.0	

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		١	Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	F	ull-Time	Part-Time	FTE
Administrators/Assistant Administrators	13	0	13.0	Surgical Personnel		4	3	5.8
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		4	9	9.1
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		0	4	0.7
Dental Hygienists	0	0	0.0	Occupational Therapists		0	0	0.0
Registered Nurses	11	99	76.4	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		2	5	4.9
Licensed Practical Nurses	1	3	3.4	Physical Therapy Assistants/Aides		0	1	0.9
Ancillary Nursing Personnel	5	16	14.7	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		2	19	8.1
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		3	3	4.4
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		23	10	28.7
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		54	46	73.9
Pharmacy Personnel	7	8	13.1					
Clinical Laboratory Personnel	9	15	17.8		Total	144	245	282.7

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

### 046 Hudson Hospital & Clinics

Hudson, WI 54016			All GMS Hospitals		Analysis Area		Volume Group		FY 2023 vs. 2022	
Selected Financial Statistics		FY 2023	Value	Ratio	5A Value	Ratio	5 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$75,649,672	43.6%	48.2%	0.90	51.7%	0.84	51.3%	0.85	42.0%	1.04
Medical Assistance	\$18,437,837	10.6%	14.2%	0.75	12.2%	0.87	15.3%	0.69	10.6%	1.01
Commercial	\$74,589,579	43.0%	32.4%	1.33	31.5%	1.36	29.5%	1.46	44.7%	0.96
All Other	\$4,901,073	2.8%	5.2%	0.54	4.7%	0.61	3.8%	0.74	2.7%	1.06
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$48,519,836	28.0%	37.1%	0.75	34.8%	0.80	39.7%	0.70	26.1%	1.07
Medical Assistance	\$11,588,282	6.7%	11.2%	0.60	8.8%	0.75	12.1%	0.55	6.8%	0.98
Commercial	\$32,851,655	18.9%	14.9%	1.27	10.5%	1.81	13.1%	1.44	19.7%	0.96
Charity Care	\$1,388,675	0.8%	0.7%	1.10	0.4%	2.13	0.8%	0.98	0.4%	2.20
Bad Debt	\$2,612,874	1.5%	0.8%	1.78	1.1%	1.32	1.2%	1.27	1.1%	1.34
All Other	\$3,478,635	2.0%	3.1%	0.64	3.0%	0.66	2.2%	0.90	2.4%	0.82
Total Deductions	\$100,439,957	57.9%	67.9%	0.85	58.7%	0.99	69.2%	0.84	56.4%	1.03
Other Revenue & Net Gains of	•									
Other Revenue as % of Tota		7.4%	6.4%	1.16	4.2%	1.77	3.8%	1.94	7.5%	0.99
Net Gains/Losses as % of N	let Income	40.2%	11.1%	3.63	33.8%	1.19	15.2%	2.63	N/A	N/A
Expenses as % of Total Expe	nses									
Salary/Fringe Benefits	\$33,251,283	45.7%	41.6%	1.10	48.8%	0.94	40.1%	1.14	43.1%	1.06
Supplies & Services	\$35,985,988	49.4%	52.7%	0.94	46.5%	1.06	54.4%	0.91	51.2%	0.97
Capital Component	\$3,540,100	4.9%	5.7%	0.85	4.7%	1.04	5.5%	0.89	5.6%	0.86
Fiscal Statistics	•									
Operating Margin (%)		7.9%	6.4%	1.24	4.9%	1.62	5.0%	1.58	15.0%	0.53
Total Hospital Net Income (	%)	12.5%	7.1%	1.76	7.2%	1.74	5.8%	2.15	11.8%	1.06
Return on Equity (%)	•	8.7%	3.1%	2.86	1.3%	6.70	2.3%	3.78	7.9%	1.11
Current Ratio		6.0	2.9	2.08	1.1	5.31	2.8	2.14	4.7	1.28
Days in Net Patient Accounts Receivable		40.9	85.9	0.48	210.1	0.19	86.5	0.47	39.3	1.04
Average Payment Period		39.2	125.5	0.31	460.7	0.09	128.9	0.30	47.2	0.83
Equity Financing (%)		90.6%	57.8%	1.57	38.6%	2.35	62.5%	1.45	82.8%	1.09
Long-Term Debt to Equity R	Ratio	0.0	0.4	N/A	0.9	N/A	0.3	N/A	0.0	N/A
Times Interest Earned		100.9	12.0	8.39	22.9	4.40	12.9	7.80	30.4	3.32
Total Asset Turnover		0.7	0.4	1.55	0.2	3.75	0.4	1.68	0.7	0.95
Average Age of Plant (Years	s)	16.3	19.6	0.83	56.0	0.29	21.5	0.76	15.8	1.03
Increase (Decrease) Total N	Net Patient Revenue	2.2%	3.9%	0.55	7.4%	0.29	0.2%	11.38	9.5%	0.23
Outpatient Gross Revenue	(% of Total GPR)	83.0%	67.6%	1.23	76.6%	1.08	74.2%	1.12	82.1%	1.01
Net Revenue Statistics	• • • • • • • • • • • • • • • • • • • •									
Inpatient Net Revenue per I	Discharge	\$11,050	\$19,469	0.57	\$17,024	0.65	\$12,524	0.88	\$11,453	0.96
Inpatient Net Revenue per [	Day	\$3,195	\$3,859	0.83	\$3,633	0.88	\$2,770	1.15	\$3,190	1.00
Outpatient Net Revenue pe	r Visit	\$1,355	\$875	1.55	\$979	1.38	\$766	1.77	\$1,132	1.20
Income Statement			Assets			:	Liabilities & Fund Balances			
Gross Patient Revenue (GPR)	\$173,578,160	Cash & Ca	Cash & Cash Equivalents			Curre	Current Liabilities		\$7	7,457,141
Less Deductions	\$100,439,957		Receivables		\$27,249,820 \$8,200,782	Long-Term Debt			\$0	
Net Patient Revenue	\$73,138,203	Other Receivables			\$249,637	Other Liabilities			\$3,769,813	
Plus Other Revenue	\$5,864,018					Subtotal			\$11,226,954	
Total Revenue	\$79,002,223	Land, Build	lings & Equipmen	nt (Net)	\$33,607,792	:	:			
Less Expenses	\$72,777,371	Other Asse		. ,	\$49,614,535	Unres	stricted Fund Ba	lance	\$107	7,695,611
Non-Operating Gains/Losses	\$4,178,404	:				Restr	icted Fund Bala		\$0	
Net Income	\$10,403,256	Total Asset	S		\$118,922,566	Total	Liabilities & Fun	d Balance	\$118	3,922,565

## 048 Mercy Health Hospital and Trauma Center - Janesville

1000 Mineral Point Ave Janesville, WI 53548 608-756-6000 Fiscal Year: Type:

07/01 to 06/30 GMS County: Analysis Area: Rock Southern (1)

Volume Group: 6

Control:

Other Not-For-Profit

General Medical & Surgical

000-730-0000		Contro	iller Not-For-Fit	JIIL T					
		All GMS Ho	spitals	Analysis	Area	Volume G	roup	FY 2023 vs.	2022
				1		6			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	70.0%	61.5%	1.14	59.9%	1.17	62.5%	1.12	72.4%	0.97
Obstetrics	30.6%	41.1%	0.75	39.5%	0.09	35.5%	0.86	28.0%	1.09
Pediatrics	0.0%	67.0%	N/A	66.9%	N/A	90.3%	N/A	0.0%	N/A
Total Hospital	63.0%	61.6%	1.02	61.8%	1.02	61.3%	1.03	68.1%	0.92
Average Census (Patients)									
Adult Medical-Surgical	39.9	24.9	1.60	26.8	1.49	27.9	1.43	41.3	0.97
Obstetrics	3.7	5.0	0.73	4.5	0.81	4.2	0.88	3.4	1.09
Pediatrics	0.0	1.7	N/A	2.8	N/A	3.6	N/A	0.0	N/A
Total Hospital	79.3	44.9	1.77	55.6	1.43	54.3	1.46	81.7	0.97
Average Length of Stay (Days)									
Adult Medical-Surgical	4.9	4.5	1.08	4.5	1.08	4.4	1.11	5.2	0.94
Obstetrics	1.8	2.4	0.76	2.6	0.72	2.4	0.77	1.8	1.04
Pediatrics	0.0	3.8	N/A	4.6	N/A	3.4	N/A	0.0	N/A
Total Hospital	5.1	4.9	1.05	5.1	1.01	4.7	1.08	5.2	0.97
Surgical Operations									
Inpatient	1,495	989	1.51	948	1.58	1,120	1.33	1,638	0.91
Outpatient	5,635	4,208	1.34	4,423	1.27	5,321	1.06	5,031	1.12
Inpatient as % of All Surgeries	21.0%	19.0%	1.10	17.6%	1.19	17.4%	1.21	24.6%	0.85
Outpatient Visits									
Non-Emergency Visits	858,438	131,799	6.51	185,542	4.63	201,183	4.27	880,772	0.97
Emergency Visits	25,124	16,822	1.49	18,373	1.37	23,507	1.07	24,506	1.03
Full-Time Equivalents (FTEs)									
Administrators	2.0	17.5	0.11	18.2	0.11	18.1	0.11	4.0	0.50
Nurses, Licensed	280.9	232.9	1.21	281.6	1.00	312.2	0.90	288.1	0.98
Ancillary Nursing Personnel	70.7	42.6	1.66	39.5	1.79	44.9	1.58	51.1	1.38
All Other Personnel	568.2	453.0	1.25	649.6	0.87	592.5	0.96	562.1	1.01
Total FTEs	921.8	746.0	1.24	989.0	0.93	967.7	0.95	905.2	1.02
FTEs per 100 Patient Census (Adjusted)									
Administrators	0.7	12.3	0.06	11.4	0.06	9.7	0.07	1.5	0.48
Nurses, Licensed	99.8	163.8	0.61	176.3	0.57	167.7	0.60	106.0	0.94
Ancillary Nursing Personnel	25.1	30.0	0.84	24.8	1.02	24.1	1.04	18.8	1.34
All Other Personnel	201.9	318.6	0.63	406.7	0.50	318.3	0.63	206.8	0.98
Total FTEs	327.6	524.6	0.62	619.1	0.53	519.9	0.63	333.1	0.98
Total Hospital:	Contract with:		Medic	care-certified S	wina Beds:		Newborn	Nursery:	

Yes

Yes

126	
5,694	
28,960	
	5,694

Contract with:

Health Maintenance
Organization (HMO)

Preferred Provider
Organization (PPO)

Medicare-certified Swing Beds: Average Beds Used Discharges Inpatient Days 
 Newborn Nursery:

 0
 Bassinets
 10

 0
 Total Births
 686

 0
 Newborn Days
 1,044

# 048 Mercy Health Hospital and Trauma Center - Janesville

Janesville, WI 53548

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	2	57	2,967	14,555	70.0%	39.9	4.9
Orthopedic	2	18	800	4,202	64.0%	11.5	5.3
Rehabilitation & Physical Medicine	4	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	12	728	1,341	30.6%	3.7	1.8
Psychiatric	3	12	442	1,782	40.7%	4.9	4.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	1	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	4	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	15	448	3,464	63.3%	9.5	7.7
Step-Down (Special Care)	2	12	562	3,616	82.6%	9.9	6.4
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5_	0	0_	0_	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	2	0	2.0	Surgical Personnel	19	15	24.6
Physicians & Dentists	51	42	57.6	Radiological Services Personnel	17	40	37.5
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	8	6	8.6
Dental Hygienists	0	0	0.0	Occupational Therapists	1	0	1.0
Registered Nurses	194	230	269.7	Occupational Therapy Assistants/Aides	1	0	1.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists	3	2	3.8
Licensed Practical Nurses	2	6	2.8	Physical Therapy Assistants/Aides	1	2	2.7
Ancillary Nursing Personnel	38	118	70.7	Recreational Therapists	0	0	0.0
Physician Assistants	3	2	3.0	Dietitians & Nutritionists	2	1	2.8
Nurse Practitioners	4	5	7.3	Psychologists	0	0	0.0
Certified Registered Nurse Anesthetists	1	0	1.0	Social Workers	4	5	4.8
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals	101	105	129.4
Health Info Mgmt-Administrators/Technicians	9	1	9.8	All Other Personnel	187	96	226.5
Pharmacy Personnel	17	15	20.2				
Clinical Laboratory Personnel	21	22	28.8		Total 688	722	921.8

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 048 Mercy Health Hospital and Trauma Center - Janesville

Selected Financial Statistics	% 1.03 % 0.94 % 1.00 % 0.96 % 1.03 % 0.94 % 1.01 % 0.69 % 1.06 % 1.06
Medicare         \$628,084,331         46.7%         48.2%         0.97         43.0%         1.09         44.9%         1.04         45.2           Medical Assistance         \$152,268,728         11.3%         14.2%         0.80         12.2%         0.93         18.0%         0.63         12.1           Commercial         \$347,478,588         25.9%         32.4%         0.80         35.7%         0.72         32.5%         0.79         25.9           All Other         \$215,746,307         16.1%         5.2%         3.07         9.2%         1.74         4.6%         3.53         16.8°           Deductions as % of Total Gross Patient Revenue         Medical Assistance         \$124,678,709         9.3%         11.2%         0.83         9.7%         0.95         14.0%         0.66         9.8°           Commercial         \$181,401,240         13.5%         14.9%         0.90         17.9%         0.75         13.9%         0.97         13.3           Charity Care         \$3,241,134         0.2%         0.7%         0.33         0.6%         0.39         0.5%         0.45         0.4           Bad Debt         \$20,955,484         1.6%         0.8%         1.84         0.9%         1.0	% 0.94 % 1.00 % 0.96 % 1.03 % 0.94 % 1.01 % 0.69 % 1.06 % 1.00
Medical Assistance	% 0.94 % 1.00 % 0.96 % 1.03 % 0.94 % 1.01 % 0.69 % 1.06 % 1.00
Commercial \$347,478,588; 25.9% 32.4% 0.80 35.7% 0.72 32.5% 0.79 25.9 All Other \$215,745,307; 16.1% 5.2% 3.07 9.2% 1.74 4.6% 3.53 16.8 Paductions as % of Total Gross Patient Revenue Medicare \$505,608,684; 37.6% 37.1% 1.01 33.3% 1.13 35.8% 1.05 36.5 Medical Assistance \$124,678,709; 9.3% 11.2% 0.83 9.7% 0.95 14.0% 0.66 9.8 Commercial \$181,401,240; 13.5% 14.9% 0.90 17.9% 0.75 13.9% 0.97 13.3 Charity Care \$3,241,134; 0.2% 0.7% 0.33 0.6% 0.39 0.5% 0.45 0.45 Bad Debt \$20,955,484; 1.6% 0.8% 1.84 0.9% 1.70 0.8% 1.88 1.5 All Other \$141,134,994; 10.5% 3.1% 3.35 5.1% 2.07 2.9% 3.65 10.5 Total Deductions \$977,020,245; 72.7% 67.9% 1.07 67.5% 1.08 67.9% 1.07 71.9 Other Revenue & % of Total Revenue \$3,241,134, 9.2% 11.1% 2.11 53.3% 0.44 10.0% 2.34 N// Expenses as % of Total Expenses as % of Total Expenses as % of Total Expenses as % of Total Expenses as % of Total Expenses as % of Total Expenses as % of Total Expenses as % of Total Expenses as % of Total Expenses as % of Total Expenses (\$20,211,967; 40.9% 41.6% 0.98 45.0% 0.91 43.9% 0.93 40.3% Supplies & Services \$266,166,611 53.8% 52.7% 1.02 48.7% 1.11 49.1% 1.10 54.1% Capital Component \$25,984,840; 5.3% 5.7% 1.02 48.7% 1.11 49.1% 1.10 54.1% Days in Net Patient Accounts Receivable 22.4 85.9 0.26 65.9 0.34 11.99 0.19 2.5 Average Payment Period 78.1 125.5 0.62 98.2 0.80 22.9.7 0.34 76.2 Current Ratio 0.0 0.4 N/A 0.4 N/A 0.4 N/A 0.5 N/A 0.5 N/A 0.6 Total Hospital Net Income 78.1 12.5 5.6% 57.8% 1.00 50.5% 1.14 53.3% 1.08 54.5 Long-Term Debt to Equity Ratio 0.0 0.4 N/A 0.4 N/A 0.5 N/A	%       1.00         %       0.96         %       1.03         %       0.94         %       1.01         %       0.69         %       1.06         %       1.00
All Other   \$215,745,307    16.1%   5.2%   3.07   9.2%   1.74   4.6%   3.53   16.8	% 0.96 % 1.03 % 0.94 % 1.01 % 0.69 % 1.06 % 1.00
Deductions as % of Total Gross Patient Revenue   Medicare   \$505,608,684   37.6%   37.1%   1.01   33.3%   1.13   35.8%   1.05   36.5   Medical Assistance   \$124,678,709   9.3%   11.2%   0.83   9.7%   0.95   14.0%   0.66   9.8   Commercial   \$181,401,240   13.5%   14.9%   0.90   17.9%   0.75   13.9%   0.97   13.3   Charity Care   \$3,241,134   0.2%   0.7%   0.33   0.6%   0.39   0.5%   0.45	% 1.03 % 0.94 % 1.01 % 0.69 % 1.06 % 1.00
Medicare         \$505,608,684         37.6%         37.1%         1.01         33.3%         1.13         35.8%         1.05         36.5           Medical Assistance         \$124,678,709         9.3%         11.2%         0.83         9.7%         0.95         14.0%         0.66         9.8           Commercial         \$181,401,240!         13.5%         14.9%         0.90         17.9%         0.75         13.9%         0.97         13.3           Charity Care         \$3,241,134!         0.2%         0.7%         0.33         0.6%         0.39         0.5%         0.45         0.4           Bad Debt         \$20,955,484!         1.6%         0.8%         1.84         0.9%         1.70         0.8%         1.88         1.5           Other         \$141,134,994         10.5%         3.1%         3.55         5.1%         2.07         2.9%         3.65         10.5           Other Revenue as % of Total Expenses         20ther Revenue as % of Total Expenses         315.%         6.4%         4.92         3.6%         8.68         6.1%         5.17         31.5%           Net Gains/Losses as % of Net Income         23.4%         11.1%         2.11         53.3%         0.44         10.0%         2	% 0.94 % 1.01 % 0.69 % 1.06 % 1.00
Medical Assistance	% 0.94 % 1.01 % 0.69 % 1.06 % 1.00
Commercial   \$181,401,240   13.5%   14.9%   0.90   17.9%   0.75   13.9%   0.97   13.3°   Charity Care   \$3,241,134   0.2%   0.7%   0.33   0.6%   0.39   0.5%   0.45   0.	% 1.01 % 0.69 % 1.06 % 1.00
Charity Care         \$3,241,134         0.2%         0.7%         0.33         0.6%         0.39         0.5%         0.45         0.4           Bad Debt         \$20,955,484         1.6%         0.8%         1.84         0.9%         1.70         0.8%         1.88         1.5           All Other         \$141,134,994         10.5%         3.1%         3.35         5.1%         2.07         2.9%         3.65         10.5°           Total Deductions         \$977,020,245         72.7%         67.9%         1.07         67.5%         1.08         67.9%         1.07         71.9°           Other Revenue & Net Gains or Losses           Other Revenue & Net Gains or Losses         0.64%         4.92         3.6%         8.68         6.1%         5.17         71.5°           Other Revenue as % of Total Revenue         31.5%         6.4%         4.92         3.6%         8.68         6.1%         5.17         31.5°           Net Gains/Losses as % of Net Income         23.4%         11.1%         2.11         53.3%         0.44         10.0%         2.34         N//           Expenses as % of Total Expenses           Salary/Fringe Benefits         \$202,211,967         40.9%         41.6%	% 0.69 % 1.06 % 1.00
Bad Debt         \$20,955,484         1.6%         0.8%         1.84         0.9%         1.70         0.8%         1.88         1.5           All Other         \$141,134,994         10.5%         3.1%         3.35         5.1%         2.07         2.9%         3.65         10.5           Total Deductions         \$977,020,245         72.7%         67.9%         1.07         67.5%         1.08         67.9%         1.07         71.9           Other Revenue & Net Gains or Losses           Other Revenue as % of Total Revenue         31.5%         6.4%         4.92         3.6%         8.68         6.1%         5.17         31.5%           Net Gains/Losses as % of Total Expenses         8.0f Total Expenses         8.68         6.1%         5.17         31.5%           Salary/Fringe Benefits         \$202,211,967         40.9%         41.6%         0.98         45.0%         0.91         43.9%         0.93         40.3%           Supplies & Services         \$266,166,611         53.8%         52.7%         1.02         48.7%         1.11         49.1%         1.10         54.1%           Capital Component         \$25,984,840         5.3%         5.7%         0.91         6.4%         0.82         6.9%	% 1.06 % 1.00
Bad Debt         \$20,955,484         1.6%         0.8%         1.84         0.9%         1.70         0.8%         1.88         1.5           All Other         \$141,134,994         10.5%         3.1%         3.35         5.1%         2.07         2.9%         3.65         10.5           Total Deductions         \$977,020,245         72.7%         67.9%         1.07         67.5%         1.08         67.9%         1.07         71.9           Other Revenue & Net Gains or Losses           Other Revenue as % of Total Revenue         31.5%         6.4%         4.92         3.6%         8.68         6.1%         5.17         31.5%           Net Gains/Losses as % of Total Expenses         8.67 Interpretation         23.4%         11.1%         2.11         53.3%         0.44         10.0%         2.34         N//           Expenses as % of Total Expenses           Salary/Fringe Benefits         \$202,211,967         40.9%         41.6%         0.98         45.0%         0.91         43.9%         0.93         40.3%           Supplies & Services         \$266,166,611         53.8%         52.7%         1.02         48.7%         1.11         49.1%         1.10         54.1%           Capital Compone	% 1.00
All Other \$141,134,994 10.5% 3.1% 3.35 5.1% 2.07 2.9% 3.65 10.5 Total Deductions \$977,020,245; 72.7% 67.9% 1.07 67.5% 1.08 67.9% 1.07 71.99   Other Revenue & Net Gains or Losses   Other Revenue as % of Total Revenue  31.5% 6.4% 4.92 3.6% 8.68 6.1% 5.17 31.5% Net Gains/Losses as % of Net Income  23.4% 11.1% 2.11 53.3% 0.44 10.0% 2.34 N// Expenses as % of Total Expenses   Salary/Fringe Benefits \$202,211,967 40.9% 41.6% 0.98 45.0% 0.91 43.9% 0.93 40.3% Supplies & Services \$266,166,611 53.8% 52.7% 1.02 48.7% 1.11 49.1% 1.10 54.1% Capital Component \$25,984,840; 53.9% 5.7% 0.91 6.4% 0.82 6.9% 0.76 5.6% Fiscal Statistics   Operating Margin (%) 7.6% 6.4% 1.19 3.7% 2.02 7.1% 1.07 8.6   Total Hospital Net Income (%) 9.7% 7.1% 1.36 7.7% 1.26 7.8% 1.23 6.0   Return on Equity (%) 6.1% 3.1% 1.99 3.8% 1.59 2.1% 2.89 3.7   Current Ratio 4.3 2.9 1.49 3.0 1.41 2.2 1.94 4   Average Payment Period 78.1 125.5 0.62 98.2 0.80 229.7 0.34 76   Equity Financing (%) 57.6% 57.8% 1.00 50.5% 1.14 53.3% 1.08 54.5   Long-Term Debt to Equity Ratio 0.0 0.4 N/A 0.4 N/A 0.5 N/A 0.5 Total Asset Turnover 0.6 0.4 1.44 0.5 1.29 0.3 2.31 0.0   Total Asset Turnover 0.6 0.4 1.44 0.5 1.29 0.3 2.31 0.0   Total Asset Turnover 0.6 0.4 1.44 0.5 1.29 0.3 2.31 0.0   Total Asset Turnover 0.6 0.6 0.4 1.44 0.5 1.29 0.3 2.31 0.0   Total Asset Turnover 0.6 0.6 0.4 1.44 0.5 1.29 0.3 2.31 0.0   Total Asset Turnover 0.6 0.6 0.4 1.44 0.5 1.29 0.3 2.31 0.0   Total Asset Turnover 0.6 0.6 0.4 0.4 0.4 0.5 0.5 0.5   Total Asset Turnover 0.6 0.6 0.4 0.4 0.4 0.5 0.5 0.5   Total Asset Turnover 0.6 0.6 0.4 0.4 0.4 0.5 0.5 0.5   Total Asset Turnover 0.6 0.6 0.4 0.4 0.4 0.5 0.5 0.5   Total Asset Turnover 0.6 0.6 0.4 0.4 0.4 0.5 0.5 0.5   Total Asset Turnover 0.6 0.6 0.4 0.4 0.4 0.5 0.5 0.5   Total Asset Turnover 0.6 0.6 0.4 0.4 0.4 0.5 0.5 0.5   Total Asset Turnover 0.6 0.6 0.4 0.4 0.4 0.5 0.5 0.5   Total Asset Turnover 0.6 0.6 0.4 0.4 0.4 0.5 0.5 0.5   Total Asset Turnover 0.6 0.6 0.4 0.4 0.4 0.5 0.5 0.5   Total Asset Turnover 0.6 0.6 0.4 0.4 0.4 0.5 0.5 0.5   Total Asset Turnov	
Total Deductions         \$977,020,245         72.7%         67.9%         1.07         67.5%         1.08         67.9%         1.07         71.9°           Other Revenue & Net Gains or Losses         Other Revenue as % of Total Revenue         31.5%         6.4%         4.92         3.6%         8.68         6.1%         5.17         31.5%           Net Gains/Losses as % of Net Income         23.4%         11.1%         2.11         53.3%         0.44         10.0%         2.34         N//           Expenses as % of Total Expenses         Salary/Fringe Benefits         \$202,211,967         40.9%         41.6%         0.98         45.0%         0.91         43.9%         0.93         40.3%           Supplies & Services         \$266,166,611         53.8%         52.7%         1.02         48.7%         1.11         49.1%         1.10         54.1%           Capital Component         \$25,984,840         5.3%         5.7%         0.91         6.4%         0.82         6.9%         0.76         5.6°           Fiscal Statistics         90         7.6%         6.4%         1.19         3.7%         2.02         7.1%         1.07         8.6°           Total Hospital Net Income (%)         7.6%         6.4%         1.19         <	1.01
Other Revenue & Net Gains or Losses           Other Revenue as % of Total Revenue         31.5%         6.4%         4.92         3.6%         8.68         6.1%         5.17         31.5%           Net Gains/Losses as % of Net Income         23.4%         11.1%         2.11         53.3%         0.44         10.0%         2.34         N//           Expenses as % of Total Expenses         Salary/Fringe Benefits         \$202,211,967         40.9%         41.6%         0.98         45.0%         0.91         43.9%         0.93         40.3%           Supplies & Services         \$266,166,611         53.8%         52.7%         1.02         48.7%         1.11         49.1%         1.10         54.1%           Capital Component         \$25,984,840         5.3%         5.7%         0.91         6.4%         0.82         6.9%         0.76         5.6%           Fiscal Statistics           Operating Margin (%)         7.6%         6.4%         1.19         3.7%         2.02         7.1%         1.07         8.6           Total Hospital Net Income (%)         9.7%         7.1%         1.36         7.7%         1.26         7.8%         1.23         6.0           Return on Equity (%)         6.1%	/0 I.UT
Other Revenue as % of Total Revenue Net Gains/Losses as % of Net Income         31.5% (a.4%)         6.4% (b.4%)         4.92 (b.4%)         3.6% (b.4%)         8.68 (b.1%)         5.17 (b.4%)         31.5% (b.4%)         4.92 (b.4%)         3.6% (b.4%)         8.68 (b.1%)         5.17 (b.4%)         31.5% (b.4%)         4.92 (b.4%)         3.6% (b.4%)         3.6% (b.4%)         3.6% (b.4%)         3.6% (b.4%)         3.6% (b.4%)         3.1% (b.4%)         3.1% (b.4%)         3.1% (b.4%)         3.1% (b.4%)         3.1% (b.4%)         3.1% (b.4%)         3.1% (b.4%)         3.1% (b.4%)         3.11 (b.4%)         4.3% (b.4%)	
Net Gains/Losses as % of Net Income         23.4%         11.1%         2.11         53.3%         0.44         10.0%         2.34         N//           Expenses as % of Total Expenses         Salary/Fringe Benefits         \$202,211,967         40.9%         41.6%         0.98         45.0%         0.91         43.9%         0.93         40.3%           Supplies & Services         \$266,166,611         53.8%         52.7%         1.02         48.7%         1.11         49.1%         1.10         54.1%           Capital Component         \$25,984,840         5.3%         5.7%         0.91         6.4%         0.82         6.9%         0.76         5.6%           Fiscal Statistics         Operating Margin (%)         7.6%         6.4%         1.19         3.7%         2.02         7.1%         1.07         8.6           Total Hospital Net Income (%)         9.7%         7.1%         1.36         7.7%         1.26         7.8%         1.23         6.0           Return on Equity (%)         6.1%         3.1%         1.99         3.8%         1.59         2.1%         2.89         3.7           Current Ratio         4.3         2.9         1.49         3.0         1.41         2.2         1.94         4	6 1.00
Expenses as % of Total Expenses   Salary/Fringe Benefits   \$202,211,967   40.9%   41.6%   0.98   45.0%   0.91   43.9%   0.93   40.3%   Supplies & Services   \$266,166,611   53.8%   52.7%   1.02   48.7%   1.11   49.1%   1.10   54.1%   Capital Component   \$25,984,840   5.3%   5.7%   0.91   6.4%   0.82   6.9%   0.76   5.6%	
Salary/Fringe Benefits         \$202,211,967         40.9%         41.6%         0.98         45.0%         0.91         43.9%         0.93         40.3%           Supplies & Services         \$266,166,611         53.8%         52.7%         1.02         48.7%         1.11         49.1%         1.10         54.1%           Capital Component         \$25,984,840         5.3%         5.7%         0.91         6.4%         0.82         6.9%         0.76         5.6%           Fiscal Statistics           Operating Margin (%)         7.6%         6.4%         1.19         3.7%         2.02         7.1%         1.07         8.6           Total Hospital Net Income (%)         9.7%         7.1%         1.36         7.7%         1.26         7.8%         1.23         6.0           Return on Equity (%)         6.1%         3.1%         1.99         3.8%         1.59         2.1%         2.89         3.7           Current Ratio         4.3         2.9         1.49         3.0         1.41         2.2         1.94         4           Days in Net Patient Accounts Receivable         22.4         85.9         0.26         65.9         0.34         119.9         0.19         25 <tr< td=""><td></td></tr<>	
Supplies & Services         \$266,166,611         53.8%         52.7%         1.02         48.7%         1.11         49.1%         1.10         54.1%           Capital Component         \$25,984,840         5.3%         5.7%         0.91         6.4%         0.82         6.9%         0.76         5.6%           Fiscal Statistics           Operating Margin (%)         7.6%         6.4%         1.19         3.7%         2.02         7.1%         1.07         8.6°           Total Hospital Net Income (%)         9.7%         7.1%         1.36         7.7%         1.26         7.8%         1.23         6.0°           Return on Equity (%)         6.1%         3.1%         1.99         3.8%         1.59         2.1%         2.89         3.7°           Current Ratio         4.3         2.9         1.49         3.0         1.41         2.2         1.94         4           Days in Net Patient Accounts Receivable         22.4         85.9         0.26         65.9         0.34         119.9         0.19         25           Average Payment Period         78.1         125.5         0.62         98.2         0.80         229.7         0.34         76           Equity Financing (	6 1.01
Capital Component         \$25,984,840         5.3%         5.7%         0.91         6.4%         0.82         6.9%         0.76         5.6%           Fiscal Statistics           Operating Margin (%)         7.6%         6.4%         1.19         3.7%         2.02         7.1%         1.07         8.6°           Total Hospital Net Income (%)         9.7%         7.1%         1.36         7.7%         1.26         7.8%         1.23         6.0°           Return on Equity (%)         6.1%         3.1%         1.99         3.8%         1.59         2.1%         2.89         3.7°           Current Ratio         4.3         2.9         1.49         3.0         1.41         2.2         1.94         4           Days in Net Patient Accounts Receivable         22.4         85.9         0.26         65.9         0.34         119.9         0.19         25           Average Payment Period         78.1         125.5         0.62         98.2         0.80         229.7         0.34         76           Equity Financing (%)         57.6%         57.8%         1.00         50.5%         1.14         53.3%         1.08         54.5°           Long-Term Debt to Equity Ratio <td< td=""><td></td></td<>	
Fiscal Statistics         Operating Margin (%)         7.6%         6.4%         1.19         3.7%         2.02         7.1%         1.07         8.6°           Total Hospital Net Income (%)         9.7%         7.1%         1.36         7.7%         1.26         7.8%         1.23         6.0°           Return on Equity (%)         6.1%         3.1%         1.99         3.8%         1.59         2.1%         2.89         3.7°           Current Ratio         4.3         2.9         1.49         3.0         1.41         2.2         1.94         4           Days in Net Patient Accounts Receivable         22.4         85.9         0.26         65.9         0.34         119.9         0.19         25           Average Payment Period         78.1         125.5         0.62         98.2         0.80         229.7         0.34         76           Equity Financing (%)         57.6%         57.8%         1.00         50.5%         1.14         53.3%         1.08         54.5°           Long-Term Debt to Equity Ratio         0.0         0.4         N/A         0.4         N/A         0.5         N/A         0           Times Interest Earned         10.5         12.0         0.87 <td< td=""><td></td></td<>	
Operating Margin (%)         7.6%         6.4%         1.19         3.7%         2.02         7.1%         1.07         8.6°           Total Hospital Net Income (%)         9.7%         7.1%         1.36         7.7%         1.26         7.8%         1.23         6.0°           Return on Equity (%)         6.1%         3.1%         1.99         3.8%         1.59         2.1%         2.89         3.7°           Current Ratio         4.3         2.9         1.49         3.0         1.41         2.2         1.94         4           Days in Net Patient Accounts Receivable         22.4         85.9         0.26         65.9         0.34         119.9         0.19         25           Average Payment Period         78.1         125.5         0.62         98.2         0.80         229.7         0.34         76           Equity Financing (%)         57.6%         57.8%         1.00         50.5%         1.14         53.3%         1.08         54.5°           Long-Term Debt to Equity Ratio         0.0         0.4         N/A         0.4         N/A         0.5         N/A         0           Times Interest Earned         10.5         12.0         0.87         9.1         1.15	1
Total Hospital Net Income (%)         9.7%         7.1%         1.36         7.7%         1.26         7.8%         1.23         6.0°           Return on Equity (%)         6.1%         3.1%         1.99         3.8%         1.59         2.1%         2.89         3.7°           Current Ratio         4.3         2.9         1.49         3.0         1.41         2.2         1.94         4           Days in Net Patient Accounts Receivable         22.4         85.9         0.26         65.9         0.34         119.9         0.19         25           Average Payment Period         78.1         125.5         0.62         98.2         0.80         229.7         0.34         76           Equity Financing (%)         57.6%         57.8%         1.00         50.5%         1.14         53.3%         1.08         54.5°           Long-Term Debt to Equity Ratio         0.0         0.4         N/A         0.4         N/A         0.5         N/A         0           Times Interest Earned         10.5         12.0         0.87         9.1         1.15         9.1         1.16         6           Total Asset Turnover         0.6         0.4         1.44         0.5         1.29 <t< td=""><td>% 0.88</td></t<>	% 0.88
Return on Equity (%)         6.1%         3.1%         1.99         3.8%         1.59         2.1%         2.89         3.7°           Current Ratio         4.3         2.9         1.49         3.0         1.41         2.2         1.94         4           Days in Net Patient Accounts Receivable         22.4         85.9         0.26         65.9         0.34         119.9         0.19         25           Average Payment Period         78.1         125.5         0.62         98.2         0.80         229.7         0.34         76           Equity Financing (%)         57.6%         57.8%         1.00         50.5%         1.14         53.3%         1.08         54.5°           Long-Term Debt to Equity Ratio         0.0         0.4         N/A         0.4         N/A         0.5         N/A         0           Times Interest Earned         10.5         12.0         0.87         9.1         1.15         9.1         1.16         6           Total Asset Turnover         0.6         0.4         1.44         0.5         1.29         0.3         2.31         0	
Current Ratio         4.3         2.9         1.49         3.0         1.41         2.2         1.94         4           Days in Net Patient Accounts Receivable         22.4         85.9         0.26         65.9         0.34         119.9         0.19         25           Average Payment Period         78.1         125.5         0.62         98.2         0.80         229.7         0.34         76           Equity Financing (%)         57.6%         57.8%         1.00         50.5%         1.14         53.3%         1.08         54.5°           Long-Term Debt to Equity Ratio         0.0         0.4         N/A         0.4         N/A         0.5         N/A         0           Times Interest Earned         10.5         12.0         0.87         9.1         1.15         9.1         1.16         6           Total Asset Turnover         0.6         0.4         1.44         0.5         1.29         0.3         2.31         0	
Days in Net Patient Accounts Receivable       22.4       85.9       0.26       65.9       0.34       119.9       0.19       25         Average Payment Period       78.1       125.5       0.62       98.2       0.80       229.7       0.34       76         Equity Financing (%)       57.6%       57.8%       1.00       50.5%       1.14       53.3%       1.08       54.5°         Long-Term Debt to Equity Ratio       0.0       0.4       N/A       0.4       N/A       0.5       N/A       0         Times Interest Earned       10.5       12.0       0.87       9.1       1.15       9.1       1.16       6         Total Asset Turnover       0.6       0.4       1.44       0.5       1.29       0.3       2.31       0	
Average Payment Period         78.1         125.5         0.62         98.2         0.80         229.7         0.34         76           Equity Financing (%)         57.6%         57.8%         1.00         50.5%         1.14         53.3%         1.08         54.5°           Long-Term Debt to Equity Ratio         0.0         0.4         N/A         0.4         N/A         0.5         N/A         0           Times Interest Earned         10.5         12.0         0.87         9.1         1.15         9.1         1.16         6           Total Asset Turnover         0.6         0.4         1.44         0.5         1.29         0.3         2.31         0	
Equity Financing (%)       57.6%       57.8%       1.00       50.5%       1.14       53.3%       1.08       54.5°         Long-Term Debt to Equity Ratio       0.0       0.4       N/A       0.4       N/A       0.5       N/A       0         Times Interest Earned       10.5       12.0       0.87       9.1       1.15       9.1       1.16       6         Total Asset Turnover       0.6       0.4       1.44       0.5       1.29       0.3       2.31       0	
Long-Term Debt to Equity Ratio         0.0         0.4         N/A         0.4         N/A         0.5         N/A         0           Times Interest Earned         10.5         12.0         0.87         9.1         1.15         9.1         1.16         6           Total Asset Turnover         0.6         0.4         1.44         0.5         1.29         0.3         2.31         0	
Times Interest Earned         10.5         12.0         0.87         9.1         1.15         9.1         1.16         6           Total Asset Turnover         0.6         0.4         1.44         0.5         1.29         0.3         2.31         0	
Total Asset Turnover 0.6 0.4 1.44 0.5 1.29 0.3 2.31 0	
AVEIQUE AUG UI I I I I I I I I I I I I I I I I I	
Increase (Decrease) Total Net Patient Revenue 3.8% 3.9% 0.95 7.9% 0.47 4.1% 0.92 -2.9°	
·	
Outpatient Gross Revenue (% of Total GPR) 71.8% 67.6% 1.06 64.7% 1.11 71.5% 1.00 69.7'  Net Revenue Statistics	/0
Inpatient Net Revenue per Discharge \$19,239 \$19,469 0.99 \$21,761 0.88 \$18,306 1.05 \$19,15	55 1.00
Inpatient Net Revenue per Day \$3,783 \$3,859 0.98 \$4,214 0.90 \$3,976 0.95 \$3,63	
Income Statement Assets Liabilities & Fund Balances	
	\$101,569,599
Less Deductions \$977,020,245 Net Patient Receivables \$22,501,685 Long-Term Debt	\$0
	\$267,319,827
Plus Other Revenue \$168,270,039 Subtotal	
Total Revenue \$534,826,749 Land, Buildings & Equipment (Net) \$340,572,829	\$368,889,426
Less Expenses \$494,363,418 Other Assets \$123,018,194 Unrestricted Fund Balance	
Non-Operating Gains/Losses \$12,350,521 Restricted Fund Balance	\$500,402,261
Net Income \$52,813,852 Total Assets \$869,291,686 Total Liabilities & Fund Balance	

## 317 SSM Health St Mary's Janesville Hospital

3400 E. Racine Street Janesville, WI 53546 608-373-8011

Beds Set Up & Staffed

Discharges

Inpatient Days

50

2,598

8,779

Health Maintenance

Preferred Provider

Organization (HMO)

Organization (PPO)

Fiscal Year: 01/01 to 12/31

Type: GMS

Control:

General Medical & Surgical Religious Organization

Average Beds Used

Discharges

Inpatient Days

0

0

0

Bassinets

**Total Births** 

Newborn Days

8

454

684

County: Rock

Analysis Area: Southern (1)

Volume Group: 4

		All GMS Ho	ospitals	Analysis	Area	Volume G	roup	FY 2023 vs.	. 2022
				1		4			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	52.8%	61.5%	0.86	59.9%	0.88	42.9%	1.23	51.3%	1.03
Obstetrics	75.4%	41.1%	1.84	39.5%	0.08	20.5%	3.67	38.0%	1.98
Pediatrics	0.0%	67.0%	N/A	66.9%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	48.1%	61.6%	0.78	61.8%	0.78	39.2%	1.23	48.5%	0.99
Average Census (Patients)									
Adult Medical-Surgical	20.1	24.9	0.81	26.8	0.75	9.2	2.18	19.5	1.03
Obstetrics	3.0	5.0	0.60	4.5	0.67	1.1	2.72	3.0	0.99
Pediatrics	0.0	1.7	N/A	2.8	N/A	0.0	N/A	0.0	N/A
Total Hospital	24.1	44.9	0.54	55.6	0.43	12.6	1.91	24.2	0.99
Average Length of Stay (Days)									
Adult Medical-Surgical	3.8	4.5	0.84	4.5	0.84	3.7	1.02	4.0	0.94
Obstetrics	2.0	2.4	0.83	2.6	0.78	2.0	0.99	2.1	0.97
Pediatrics	0.0	3.8	N/A	4.6	N/A	2.0	N/A	0.0	N/A
Total Hospital	3.4	4.9	0.70	5.1	0.67	3.8	0.90	3.6	0.93
Surgical Operations									
Inpatient	454	989	0.46	948	0.48	224	2.03	497	0.91
Outpatient	2,443	4,208	0.58	4,423	0.55	2,033	1.20	3,113	0.78
Inpatient as % of All Surgeries	15.7%	19.0%	0.82	17.6%	0.89	9.9%	1.58	13.8%	1.14
Outpatient Visits									
Non-Emergency Visits	46,378	131,799	0.35	185,542	0.25	77,115	0.60	49,457	0.94
Emergency Visits	19,493	16,822	1.16	18,373	1.06	11,550	1.69	18,592	1.05
Full-Time Equivalents (FTEs)									
Administrators	3.0	17.5	0.17	18.2	0.16	10.6	0.28	7.0	0.43
Nurses, Licensed	102.3	232.9	0.44	281.6	0.36	97.4	1.05	108.7	0.94
Ancillary Nursing Personnel	0.0	42.6	N/A	39.5	N/A	15.0	N/A	0.0	N/A
All Other Personnel	172.8	453.0	0.38	649.6	0.27	210.0	0.82	196.9	0.88
Total FTEs	278.0	746.0	0.37	989.0	0.28	333.0	0.83	312.6	0.89
FTEs per 100 Patient Census (Adjusted)									
Administrators	4.1	12.3	0.33	11.4	0.36	15.0	0.27	8.9	0.46
Nurses, Licensed	138.3	163.8	0.84	176.3	0.78	138.1	1.00	138.4	1.00
Ancillary Nursing Personnel	0.0	30.0	N/A	24.8	N/A	21.2	N/A	0.0	N/A
All Other Personnel	233.7	318.6	0.73	406.7	0.57	297.9	0.78	250.6	0.93
Total FTEs	376.0	524.6	0.72	619.1	0.61	472.2	0.80	397.9	0.95
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	Nursery:	

Yes

Yes

# 317 SSM Health St Mary's Janesville Hospital

Janesville, WI 53546

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	38	1,929	7,330	52.8%	20.1	3.8
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	4	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	4	546	1,101	75.4%	3.0	2.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	1	8	123	348	11.9%	1.0	2.8
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	3	0	3.0	Surgical Personnel		6	2	7.3
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		6	32	25.0
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		4	6	4.5
Dental Hygienists	0	0	0.0	Occupational Therapists		1	1	1.0
Registered Nurses	76	66	102.3	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		0	2	0.0
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		0	0	0.0
Ancillary Nursing Personnel	0	0	0.0	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		1	0	1.0
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		42	25	50.6
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		39	28	53.8
Pharmacy Personnel	6	8	8.1					
Clinical Laboratory Personnel	15	3	17.0		Total	202	177	278.0

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 317 SSM Health St Mary's Janesville Hospital

317 SSM Health St Mary's Jane Janesville, WI 53546	ovino moopita.		All GMS Hospitals		Analysis Are	ea	Volume G	roup	FY 2023 vs. 2022	
Selected Financial Statistics		FY 2023	Value	Ratio	1 Value	Ratio	4 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$148,157,088	50.4%	48.2%	1.05	43.0%	1.17	47.9%	1.05	50.0%	1.01
Medical Assistance	\$47,588,351	16.2%	14.2%	1.14	12.2%	1.33	13.8%	1.17	15.3%	1.06
Commercial	\$86,391,596	29.4%	32.4%	0.91	35.7%	0.82	33.5%	0.88	30.9%	0.95
All Other	\$11,576,521	3.9%	5.2%	0.75	9.2%	0.43	4.8%	0.83	3.9%	1.01
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$120,537,617	41.0%	37.1%	1.11	33.3%	1.23	33.7%	1.22	40.2%	1.02
Medical Assistance	\$39,364,853	13.4%	11.2%	1.20	9.7%	1.38	10.5%	1.28	13.0%	1.03
Commercial	\$37,570,416	12.8%	14.9%	0.86	17.9%	0.72	14.1%	0.91	12.4%	1.03
Charity Care	\$2,612,764	0.9%	0.7%	1.22	0.6%	1.43	0.6%	1.45	0.3%	3.18
Bad Debt	\$195,586	0.1%	0.8%	0.08	0.9%	0.07	1.0%	0.06	1.8%	0.04
All Other	\$9,144,368	3.1%	3.1%	0.99	5.1%	0.61	2.9%	1.06	2.4%	1.31
Total Deductions	\$209,425,604	71.3%	67.9%	1.05	67.5%	1.06	62.8%	1.13	70.1%	1.02
Other Revenue & Net Gains of										
Other Revenue as % of Tota		1.2%	6.4%	0.19	3.6%	0.34	6.2%	0.20	1.1%	1.09
Net Gains/Losses as % of N		4.5%	11.1%	0.41	53.3%	0.09	28.7%	0.16	6.0%	0.76
Expenses as % of Total Expe										
Salary/Fringe Benefits	\$29,399,618	44.5%	41.6%	1.07	45.0%	0.99	47.2%	0.94	39.7%	1.12
Supplies & Services	\$32,134,065	48.6%	52.7%	0.92	48.7%	1.00	46.1%	1.05	52.6%	0.92
Capital Component	\$4,569,165	6.9%	5.7%	1.20	6.4%	1.08	6.7%	1.04	7.7%	0.89
Fiscal Statistics										
Operating Margin (%)		22.5%	6.4%	3.54	3.7%	6.03	6.7%	3.38	21.1%	1.07
Total Hospital Net Income (9	%)	23.4%	7.1%	3.29	7.7%	3.05	9.1%	2.56	22.1%	1.06
Return on Equity (%)	,,,,	1.7%	3.1%	0.55	3.8%	0.44	4.6%	0.36	3.5%	0.48
Current Ratio		195.8	2.9	68.17	3.0	64.54	14.3	13.73	72.6	2.70
Days in Net Patient Account	s Receivable	111.1	85.9	1.29	65.9	1.69	49.3	2.25	62.1	1.79
Average Payment Period		34.7	125.5	0.28	98.2	0.35	35.0	0.99	40.3	0.86
Equity Financing (%)		9.1%	57.8%	0.16	50.5%	0.18	57.4%	0.16	17.5%	0.52
Long-Term Debt to Equity R	atio	0.0	0.4	N/A	0.4	N/A	0.1	N/A	0.0	N/A
Times Interest Earned		0.0	12.0	N/A	9.1	N/A	16.7	N/A	73.8	N/A
Total Asset Turnover		0.1	0.4	0.17	0.5	0.15	0.5	0.14	0.2	0.45
Average Age of Plant (Years	:)	18.1	19.6	0.92	15.8	1.14	11.3	1.60	14.3	1.26
Increase (Decrease) Total N		-6.3%	3.9%	N/A	7.9%	N/A	3.0%	N/A	7.6%	N/A
Outpatient Gross Revenue (		68.1%	67.6%	1.01	64.7%	1.05	82.2%	0.83	69.1%	0.98
Net Revenue Statistics	(70 01 10101 01 11)		07.070			1.00.	<u>02.2</u> 70	0.00.		0.00
Inpatient Net Revenue per D	Discharge	\$12,550	\$19,469	0.64	\$21,761	0.58	\$12,086	1.04	\$11,979	1.05
Inpatient Net Revenue per D		\$3,785	\$3,859	0.04	\$4,214	0.90	\$3,093	1.22	\$3,292	1.15
Outpatient Net Revenue per		\$788	\$875	0.90	\$819	0.96	\$740	1.06	\$975	0.81
		ψ100 :			Ψ019	:	1			0.01
Income Stat		01-0-0-		ssets	<b>#400.074</b>			ties & Fun	d Balances	004 404
Gross Patient Revenue (GPR)	\$293,713,555		sh Equivalents		\$109,674		ent Liabilities		φο	5,921,494
Less Deductions	\$209,425,604		Receivables		\$25,650,424	, •	-Term Debt		<b>#4.000</b>	\$0
Net Patient Revenue	\$84,287,951	Other Rece	eivables		\$134,961		Liabilities			3,853,256
Plus Other Revenue	\$1,040,269	illand Della	linana 0 🗆i	-4 /NI-+\	<b>#00 000 404</b>	Sub	ototal		\$1,089	7,774,750
Total Revenue	\$85,328,219		lings & Equipmer	ıı (Met)	\$38,282,101		4	1	<b>#</b> 400	V EEE 400
Less Expenses	\$66,102,847	Other Asse	eis		\$1,135,152,756		stricted Fund Ba		\$109	9,555,166
Non-Operating Gains/Losses	\$914,537				<b>04 400 000 0</b>		icted Fund Bala		<b>*</b> 4.45*	\$0
Net Income	\$20,139,909	Total Asset	S		\$1,199,329,916	otal	Liabilities & Fun	d Balance	\$1,199	,329,916

### 189 Aurora Medical Center - Kenosha

Organization (PPO)

10400 75th Avenue Kenosha, WI 53142 262-948-5600

Fiscal Year: Type:

01/01 to 12/31 GMS

County: Analysis Area: General Medical & Surgical

Kenosha Southeastern (2A)

Volume Group:

Control: Other Not-For-Profit

			All GMS Ho	spitals	Analysis A	Area	Volume G	roup	FY 2023	s vs. 2022
					2A		6			
Selected Utilization Statistics		FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	. Ratio
Occupancy Rate (%)										
Adult Medical-Surgical		81.5%	61.5%	1.33	63.8%	1.28	62.5%	1.31	83.7%	0.97
Obstetrics		47.6%	41.1%	1.16	44.7%	0.09	35.5%	1.34	54.4%	0.87
Pediatrics		0.0%	67.0%	N/A	0.0%	N/A	90.3%	N/A	0.0%	N/A
Total Hospital		74.3%	61.6%	1.21	63.4%	1.17	61.3%	1.21	73.6%	1.01
Average Census (Patients)										
Adult Medical-Surgical		43.2	24.9	1.73	22.9	1.89	27.9	1.55	45.2	
Obstetrics		3.8	5.0	0.76	5.1	0.75	4.2	0.91	4.4	
Pediatrics		0.0	1.7	N/A	0.0	N/A	3.6	N/A	0.0	
Total Hospital		60.9	44.9	1.36	42.7	1.43	54.3	1.12	61.1	1.00
Average Length of Stay (Days)										
Adult Medical-Surgical		3.7	4.5	0.81	4.3	0.85	4.4	0.83	4.0	0.93
Obstetrics		6.2	2.4	2.57	2.3	2.67	2.4	2.59	4.5	1.37
Pediatrics		0.0	3.8	N/A	0.0	N/A	3.4	N/A	0.0	N/A
Total Hospital		4.4	4.9	0.91	4.5	0.99	4.7	0.94	4.4	1.00
Surgical Operations										
Inpatient		1,035	989	1.05	1,038	1.00	1,120	0.92	1,011	1.02
Outpatient		3,893	4,208	0.93	4,019	0.97	5,321	0.73	3,850	1.01
Inpatient as % of All Surgeries		21.0%	19.0%	1.10	20.5%	1.02	17.4%	1.21	20.8%	1.01
Outpatient Visits										
Non-Emergency Visits		150,617	131,799	1.14	117,094	1.29	201,183	0.75	136,345	
Emergency Visits		31,688	16,822	1.88	18,746	1.69	23,507	1.35	29,642	1.07
Full-Time Equivalents (FTEs)										
Administrators		16.9	17.5	0.96	14.2	1.19	18.1	0.93	15.8	
Nurses, Licensed		384.8	232.9	1.65	188.0	2.05	312.2	1.23	361.2	
Ancillary Nursing Personnel		70.7	42.6	1.66	37.4	1.89	44.9	1.58	73.8	
All Other Personnel		636.7	453.0	1.41	333.2	1.91	592.5	1.07	658.8	
Total FTEs		1,109.0	746.0	1.49	572.8	1.94	967.7	1.15	1,109.5	1.00
FTEs per 100 Patient Census (Ad	djusted)									
Administrators		8.6	12.3	0.70	10.1	0.85	9.7	0.89	7.4	
Nurses, Licensed		197.4	163.8	1.21	134.3	1.47	167.7	1.18	170.6	
Ancillary Nursing Personnel		36.3	30.0	1.21	26.7	1.36	24.1	1.51	34.9	
All Other Personnel		326.6	318.6	1.03	238.0	1.37	318.3	1.03	311.1	
Total FTEs		568.9	524.6	1.08	409.2	1.39	519.9	1.09	523.9	1.09
Total Hospital:		Contract with:			care-certified Sv			Newborn	•	
Beds Set Up & Staffed	82	Health Maintenance	Voc		verage Beds Use	ed	0	Bassir		12
	5,025	Organization (HMO	) Yes		ischarges		0	Total E		1,201
Inpatient Days 22	2,240	Preferred Provider		Ir	patient Days		0	Newbo	orn Days	1,942
			Vaa							

Yes

### 189 Aurora Medical Center - Kenosha

Kenosha, WI 53142

Kenosna, Wi 55142		Beds Set Up				Average	Average
Inpatient Service Area	Level of Service*	& Staffed 12/31/2023	Discharges & Transfers**	Patient Days of Care	Occupancy Rate (%)	Census (Patients)	Length of Stay (Days)
General Medical-Surgical	OCIVICO	12/01/2020	Hansiers	or oarc	rtate (70)	(i ationto)	(Days)
Adult Medical-Surgical, Acute	1	53	4,267	15,771	81.5%	43.2	3.7
Orthopedic	)	0	4,207	15,771	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
	ა ე	0	0	0			
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	<u>2</u>				0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	8	223	1,389	47.6%	3.8	6.2
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	12	512	3,647	83.3%	10.0	7.1
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	_ 1	9	111	1,433	43.6%	3.9	12.9
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care		0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Nur	nber	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-	Time	Part-Time	FTE
Administrators/Assistant Administrators	16	1	16.9	Surgical Personnel	2	27	12	33.2
Physicians & Dentists	78	24	86.5	Radiological Services Personnel	Ę	51	33	64.6
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	•	11	8	12.7
Dental Hygienists	0	0	0.0	Occupational Therapists		3	1	3.0
Registered Nurses	281	156	351.9	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		4	1	4.0
Licensed Practical Nurses	4	2	5.8	Physical Therapy Assistants/Aides		1	0	1.0
Ancillary Nursing Personnel	44	53	70.7	Recreational Therapists		0	0	0.0
Physician Assistants	16	3	16.9	Dietitians & Nutritionists		3	1	3.0
Nurse Practitioners	20	8	24.5	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	1	2	1.6	Social Workers		8	1	8.6
Clinical Nurse Specialists	1	0	1.0	All Other Health Professionals	6	32	20	69.5
Health Info Mgmt-Administrators/Technicians	26	5	29.9	All Other Personnel	14	<b>1</b> 5	60	168.7
Pharmacy Personnel	23	11	26.4					
Clinical Laboratory Personnel	27	8	29.5		Total 92	23	427	1,109.0

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

## 189 Aurora Medical Center - Kenosha

Kenosha, WI 53142	nosna		All GMS Hos	spitals	Analysis Are	a	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	2A Value	Ratio	6 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue	1 1 2020	value	rtatio	Value	rtatio	value	rtatio		rtatio
Medicare	\$427,223,338;	48.0%	48.2%	1.00	53.0%	0.91	44.9%	1.07	47.5%	1.01
Medical Assistance	\$126,004,188	14.2%	14.2%	1.00	11.4%	1.25	18.0%	0.79	13.4%	1.06
Commercial	\$295,903,759;	33.2%	32.4%	1.03	32.8%	1.01	32.5%	1.02	35.1%	0.95
All Other	\$41,315,003	4.6%	5.2%	0.89	2.8%	1.66	4.6%	1.02	4.0%	1.15
Deductions as % of Total Gro			· · · · · · · · · · · · · · · · · · ·	9.99						
Medicare	\$361,337,740	40.6%	37.1%	1.09	43.5%	0.93	35.8%	1.13	39.7%	1.02
Medical Assistance	\$104,402,834	11.7%	11.2%	1.05	9.4%	1.25	14.0%	0.84	10.9%	1.08
Commercial	\$139,800,703	15.7%	14.9%	1.05	15.9%	0.99	13.9%	1.13	15.6%	1.00
Charity Care	\$11,226,460	1.3%	0.7%	1.73	0.8%	1.53	0.5%	2.36	1.2%	1.09
Bad Debt	\$10,098,764;	1.1%	0.8%	1.34	0.9%	1.27	0.8%	1.37	1.0%	1.16
All Other	\$20,220,276	2.3%	3.1%	0.73	1.8%	1.29	2.9%	0.79	2.0%	1.14
Total Deductions	\$647,086,777	72.7%	67.9%	1.07	72.2%	1.01	67.9%	1.07	70.3%	1.03
Other Revenue & Net Gains o		! 2. ! . /0		!	! 2.2.70	!		!		!.09.
Other Revenue as % of Tota		0.7%	6.4%	0.11	4.3%	0.17	6.1%	0.12	0.3%	2.17
Net Gains/Losses as % of N		0.7 %	11.1%	0.11	4.570 N/A	0.17 N/A	10.0%	0.12	0.1%	4.66
Expenses as % of Total Expenses		0.5.70				!!//:	10.070			
Salary/Fringe Benefits	\$72,458,411	39.1%	41.6%	0.94	38.8%	1.01	43.9%	0.89	38.4%	1.02
Supplies & Services	\$95,675,734;	51.6%	52.7%	0.94	53.3%	0.97	49.1%	1.05	53.4%	0.97
Capital Component	\$17,404,724;	9.4%	5.7%	1.63	7.9%	1.18	6.9%	1.35	8.3%	1.13
Fiscal Statistics	\$17,404,7241	9.4 /0			1.970	!!0	0.970	!	0.570	!:!?.
Operating Margin (%)		24.3%	6.4%	3.82	9.2%	2.65	7.1%	3.42	22.4%	1.09
Total Hospital Net Income (%	۷)	24.4%	7.1%	3.43	8.1%	3.00	7.1%	3.42	22.4%	1.09
	0)	7.8%	3.1%	2.54	4.9%	1.59	7.8% 2.1%	3.70	7.1%	1.10
Return on Equity (%) Current Ratio		36.2	2.9		12.4	2.93	2.1%		32.3	1.10
Days in Net Patient Account	a Pagaiyahla	55.5	85.9	12.61 0.65	50.4	1.10	2.2 119.9	16.41 0.46	55.9	0.99
	s Receivable	31.2			31.3	1.10	229.7		33.3	
Average Payment Period		97.9%	125.5 57.8%	0.25	85.9%	1.14	53.3%	0.14		0.94
Equity Financing (%)	_4:_			1.70		0.02		1.84	95.0%	1.03
Long-Term Debt to Equity R	allo	0.0	0.4	0.00	0.1		0.5	0.00	0.0	0.76
Times Interest Earned		10.1	12.0	0.84	8.8	1.15	9.1	1.12	11.1	0.91
Total Asset Turnover	`	0.3	0.4	0.75	0.6	0.52	0.3	1.20	0.3	1.01
Average Age of Plant (Years		12.6	19.6	0.64	11.9	1.05	25.3	0.50	13.0	0.97
Increase (Decrease) Total N		1.5%	3.9%	0.38	0.8%	1.80	4.1%	0.37	-14.8%	N/A
Outpatient Gross Revenue (	% of lotal GPR)	72.2%	67.6%	1.07	68.7%	1.05	71.5%	1.01	71.1%	1.02
Net Revenue Statistics	· .	<b>0.45</b> 700	<b>040 400</b>	0.04	<b>#44.000</b>	4.07	#40.000	0.00	<b>#</b> 40.040	0.00
Inpatient Net Revenue per D		\$15,702	\$19,469	0.81	\$14,690	1.07	\$18,306	0.86	\$16,313	0.96
Inpatient Net Revenue per D	-	\$3,993	\$3,859	1.03	\$3,206	1.25	\$3,976	1.00	\$3,690	1.08
Outpatient Net Revenue per	Visit	\$957	\$875	1.09	\$746	1.28	\$752	1.27	\$995	0.96
Income State				sets		:		ities & Fun	d Balances	
Gross Patient Revenue (GPR)	\$890,446,287		sh Equivalents		\$497,669,079		nt Liabilities			1,999,729
Less Deductions	\$647,086,777		Receivables		\$36,985,461		Term Debt			\$661,979
Net Patient Revenue	\$243,359,510	Other Rece	eivables		\$109,822		Liabilities			\$175,661
Plus Other Revenue	\$1,776,177	1	•			Sub	total		\$15	5,837,369
Total Revenue	\$245,135,686	: Land, Build	ings & Equipmen	nt (Net)	\$225,200,693					
Less Expenses	\$185,538,869	Other Asse	ts		\$8,652,889	Unres	stricted Fund Ba	lance	\$752	2,780,575
Non-Operating Gains/Losses	\$154,750	1					icted Fund Bala			\$0
Net Income	\$59,751,567	Total Asset	S		\$768,617,944	Total	Liabilities & Fur	nd Balance	\$768	3,617,944

#### 056 Gundersen Lutheran Medical Center

1900 South Avenue La Crosse, WI 54601 608-782-7300

Fiscal Year: Type:

10/01 to 09/30

GMS General Medical & Surgical County: Analysis Area: La Crosse Southwestern (5B)

Volume Group:

		All GMS Hospitals		Analysis Area 5B		Volume G	roup	FY 2023 vs.	. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	62.0%	61.5%	1.01	47.2%	1.31	75.8%	0.82	62.4%	0.99
Obstetrics	121.5%	41.1%	2.96	53.6%	0.36	51.5%	2.36	122.3%	0.99
Pediatrics	35.5%	67.0%	0.53	32.3%	1.10	55.6%	0.64	30.6%	1.16
Total Hospital	65.8%	61.6%	1.07	51.9%	1.27	70.4%	0.93	65.6%	1.00
Average Census (Patients)									
Adult Medical-Surgical	102.2	24.9	4.10	17.2	5.93	100.5	1.02	103.0	0.99
Obstetrics	19.4	5.0	3.88	4.4	4.44	13.4	1.45	19.6	0.99
Pediatrics	3.6	1.7	2.07	0.6	6.00	4.8	2.07	3.1	1.16
Total Hospital	201.9	44.9	4.50	28.6	7.05	190.9	1.06	201.5	1.00
Average Length of Stay (Days)									
Adult Medical-Surgical	3.4	4.5	0.75	3.7	0.93	4.8	0.70	3.8	0.90
Obstetrics	2.0	2.4	0.82	2.0	0.99	2.5	0.79	3.9	0.51
Pediatrics	2.4	3.8	0.65	2.4	1.00	4.2	0.59	2.3	1.08
Total Hospital	4.3	4.9	0.88	4.2	1.01	5.2	0.83	6.3	0.68
Surgical Operations									
Inpatient	4,639	989	4.69	840	5.52	3,644	1.27	4,032	1.15
Outpatient	19,325	4,208	4.59	3,492	5.53	11,922	1.62	15,953	1.21
Inpatient as % of All Surgeries	19.4%	19.0%	1.02	19.4%	1.00	23.4%	0.83	20.2%	0.96
Outpatient Visits									
Non-Emergency Visits	699,226	131,799	5.31	137,645	5.08	419,931	1.67	728,404	0.96
Emergency Visits	66,700	16,822	3.97	15,585	4.28	42,605	1.57	64,866	1.03
Full-Time Equivalents (FTEs)									
Administrators	0.0	17.5	N/A	13.0	N/A	59.1	N/A	0.0	N/A
Nurses, Licensed	449.0	232.9	1.93	152.9	2.94	886.0	0.51	435.0	1.03
Ancillary Nursing Personnel	29.0	42.6	0.68	23.1	1.25	175.9	0.16	31.0	0.94
All Other Personnel	1,401.0	453.0	3.09	424.9	3.30	1,728.4	0.81	1,335.0	1.05
Total FTEs	1,879.0	746.0	2.52	613.9	3.06	2,849.5	0.66	1,801.0	1.04
FTEs per 100 Patient Census (Adjusted)									
Administrators	0.0	12.3	N/A	7.6	N/A	11.2	N/A	0.0	N/A
Nurses, Licensed	38.8	163.8	0.24	89.3	0.43	167.8	0.23	46.5	0.83
Ancillary Nursing Personnel	2.5	30.0	0.08	13.5	0.19	33.3	0.08	3.3	0.75
All Other Personnel	121.0	318.6	0.38	248.3	0.49	327.4	0.37	142.8	0.85
Total FTEs	162.2	524.6	0.31	358.8	0.45	539.8	0.30	192.7	0.84
Total Hospital:	Contract with:	Medicare-certified Swing Beds: Newborn					Nursery:		

307 Beds Set Up & Staffed Discharges 17,200 Inpatient Days 73,687

Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

Yes Yes Average Beds Used Discharges Inpatient Days

0 14 Bassinets 0 **Total Births** 1,709 0 Newborn Days 5,915

### 056 Gundersen Lutheran Medical Center

La Crosse, WI 54601

La Crosse, Wi 5460 i	Level of	Beds Set Up & Staffed	Discharges &	Patient Days	Occupancy	Average Census	Average Length of Stay
Inpatient Service Area	Service*	09/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	2	165	10,939	37,313	62.0%	102.2	3.4
Orthopedic	2	24	1,583	5,603	64.0%	15.4	3.5
Rehabilitation & Physical Medicine	1	20	499	6,883	94.3%	18.9	13.8
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	10	529	1,296	35.5%	3.6	2.4
Obstetrics	2	16	3,580	7,097	121.5%	19.4	2.0
Psychiatric	2	30	1,408	7,898	72.1%	21.6	5.6
Alcoholism/chemical dependency	2	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	5	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	1	4	84	145	9.9%	0.4	1.7
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	20	1,729	3,848	52.7%	10.5	2.2
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	2	18	268	3,604	54.9%	9.9	13.4
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	0	0	0.0	Surgical Personnel	53	68	53.0
Physicians & Dentists	0	0	0.0	Radiological Services Personnel	24	21	24.0
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	31	26	31.0
Dental Hygienists	0	0	0.0	Occupational Therapists	25	13	25.0
Registered Nurses	440	1,018	440.0	Occupational Therapy Assistants/Aides	4	6	4.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists	50	20	50.0
Licensed Practical Nurses	9	18	9.0	Physical Therapy Assistants/Aides	12	12	12.0
Ancillary Nursing Personnel	29	280	29.0	Recreational Therapists	4	4	4.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists	20	11	20.0
Nurse Practitioners	0	0	0.0	Psychologists	1	3	1.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers	42	30	42.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals	442	419	442.0
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel	431	136	431.0
Pharmacy Personnel	62	22	62.0				
Clinical Laboratory Personnel	33	35	33.0		Total 1,879	2,248	1,879.0

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 056 Gundersen Lutheran Medical Center

056 Gundersen Lutheran Medic	al Center				_					
La Crosse, WI 54601			All GMS Ho	spitals	Analysis Are	ea	Volume G	roup	FY 2023 vs	s. 2022
0.1.4.15		E) / 0000	.,,	5 <i>ii</i>	5B	<b>5</b> ::	7	<b>5</b> .:	F) / 0000	<b>5</b> "
Selected Financial Statistics	0 B-4'4 B	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total		44.40/	40.00/	0.04	47.00/	0.04	40.70/	0.00	40.00/	4.04
Medicare	\$1,455,400,795	44.1%	48.2%	0.91	47.0%	0.94	48.7%	0.90	43.8%	1.01
Medical Assistance	\$307,152,120	9.3%	14.2%	0.65	10.2%	0.91	13.0%	0.72	9.7%	0.96
Commercial	\$1,205,380,021	36.5%	32.4%	1.13	34.4%	1.06	32.4%	1.13	36.2%	1.01
All Other	\$335,302,774;	10.2%	5.2%	1.94	8.4%	1.20	5.9%	1.72	10.3%	0.98
Deductions as % of Total Gros		04.40/	07.40/	0.00	04.00/	4.00	20.00/	0.00	00.00/	4.04
Medicare	\$1,125,564,909;	34.1%	37.1%	0.92	34.0%	1.00	38.0%	0.90	33.8%	1.01
Medical Assistance	\$265,642,582	8.0%	11.2%	0.72	8.1%	0.99	10.4%	0.77	8.5%	0.95
Commercial	\$633,808,331	19.2%	14.9%	1.29	15.7%	1.23	15.8%	1.21	19.8%	0.97
Charity Care	\$44,109,432	1.3%	0.7%	1.83	1.1%	1.23	0.8%	1.66	0.5%	2.88
Bad Debt	\$24,157,117	0.7%	0.8%	0.86	0.9%	0.81	0.8%	0.94	0.7%	0.99
All Other	\$269,338,711	8.2%	3.1%	2.60	6.3%	1.29	3.4%	2.42	7.9%	1.03
Total Deductions	\$2,362,621,082	71.5%	67.9%	1.05	66.1%	1.08	69.2%	1.03	71.2%	1.00
Other Revenue & Net Gains or										
Other Revenue as % of Tota		32.5%	6.4%	5.08	22.5%	1.45	7.4%	4.42	34.9%	0.93
Net Gains/Losses as % of N		N/A	11.1%	N/A	110.0%	N/A	7.6%	N/A	105.7%	N/A
Expenses as % of Total Expen										
Salary/Fringe Benefits	\$751,791,301	52.7%	41.6%	1.27	54.1%	0.97	40.0%	1.32	50.8%	1.04
Supplies & Services	\$629,678,182	44.1%	52.7%	0.84	41.9%	1.05	54.9%	0.80	45.8%	0.96
Capital Component	\$45,556,036	3.2%	5.7%	0.56	4.0%	0.80	5.1%	0.63	3.4%	0.95
Fiscal Statistics										
Operating Margin (%)		-2.4%	6.4%	N/A	-0.2%	11.79	5.8%	N/A	0.3%	N/A
Total Hospital Net Income (%	(o)	-1.3%	7.1%	N/A	2.0%	N/A	6.3%	N/A	-5.6%	0.24
Return on Equity (%)	•	-0.9%	3.1%	N/A	1.6%	N/A	4.7%	N/A	-3.5%	0.27
Current Ratio		231.2	2.9	80.47	31.1	7.43	5.7	40.69	337.3	0.69
Days in Net Patient Accounts	s Receivable	69.4	85.9	0.81	60.3	1.15	57.7	1.20	66.6	1.04
Average Payment Period		1.9	125.5	0.02	10.3	0.19	46.2	0.04	1.4	1.36
Equity Financing (%)		99.3%	57.8%	1.72	87.7%	1.13	72.7%	1.37	99.4%	1.00
Long-Term Debt to Equity Ra	atio	0.0	0.4	N/A	0.1	N/A	0.2	N/A	0.0	N/A
Times Interest Earned		0.0	12.0	N/A	12.7	N/A	12.2	N/A	0.0	N/A
Total Asset Turnover		0.7	0.4	1.65	0.8	0.89	0.7	0.96	0.7	1.05
Average Age of Plant (Years	)	8.9	19.6	0.46	10.0	0.90	13.4	0.67	8.0	1.12
Increase (Decrease) Total No		-8.5%	3.9%	N/A	-2.2%	3.95	3.5%	N/A	3.1%	N/A
Outpatient Gross Revenue (		81.5%	67.6%	1.21	82.8%	0.98	62.1%	1.31	81.3%	1.00
Net Revenue Statistics	(v. 9). 1939. 9). 1 M									
Inpatient Net Revenue per D	ischarge	\$18,804	\$19,469	0.97	\$19,060	0.99	\$22,156	0.85	\$20,419	0.92
Inpatient Net Revenue per D		\$4,146	\$3,859	1.07	\$4,078	1.02	\$4,083	1.02	\$3,760	1.10
Outpatient Net Revenue per		\$837	\$875	0.96	\$880	0.95	\$987	0.85	\$806	1.04
Income State		;	•	ssets	ΨΟΟΟ	;			d Balances	1.04
Gross Patient Revenue (GPR)	\$3,303,235,713	Cach & Ca	sh Equivalents	sseis	\$378,684	Curro	nt Liabilities	illes & Full		7,307,898
,			•						φ1	
Less Deductions Not Patient Poyenue	\$2,362,621,082		t Receivables		\$178,727,997		Term Debt		<u></u>	\$0 171 889
Net Patient Revenue	\$940,614,631	Other Rece	eivables		\$23,846,432		Liabilities			6,688,471
Plus Other Revenue	\$452,969,598	lond Dull-	lingo 9 Equipmen	at (Nlat)	¢202 740 445	Sub	total		\$13	3,996,369
Total Revenue	\$1,393,584,226		lings & Equipmer	ii (ivel)	\$283,718,115	i Llane -	stricted Coad De	Janas	Φ4 OF0	004 475
Less Expenses	\$1,427,025,519	Other Asse	ะเร		\$1,487,146,316		stricted Fund Ba		\$1,959	9,821,175
Non-Operating Gains/Losses	\$14,808,839	Tatel A	_		Φ4 070 047 F44		icted Fund Bala		M4 070	\$0 047.544
Net Income	-\$18,632,454	Total Asset	S		\$1,973,817,544	iotal	Liabilities & Fur	ia Raiance	\$1,973	3,817,544

# 057 Mayo Clinic Health System - La Crosse

700 West Avenue South La Crosse, WI 54601 608-785-0

Fiscal Year: 01/01 to 12/31

Type: GMS

General Medical & Surgical

La Crosse County: Analysis Area:

Southwestern (5B)

Volume Group:

-0940 C	Control: C	Other Not-For-Profit
---------	------------	----------------------

			All GMS Hospitals Analysis Are		Area	Volume G	roup	FY 2023	vs. 2022	
Selected Utilization Statistics		FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)										_
Adult Medical-Surgical		58.9%	61.5%	0.96	47.2%	1.25	75.8%	0.78	58.5%	1.01
Obstetrics		24.4%	41.1%	0.59	53.6%	0.06	51.5%	0.47	21.3%	1.14
Pediatrics		0.0%	67.0%	N/A	32.3%	N/A	55.6%	N/A	0.0%	N/A
Total Hospital		53.9%	61.6%	0.88	51.9%	1.04	70.4%	0.77	52.7%	1.02
Average Census (Patients)										
Adult Medical-Surgical		40.0	24.9	1.61	17.2	2.32	100.5	0.40	39.8	1.01
Obstetrics		3.4	5.0	0.68	4.4	0.78	13.4	0.26	3.4	1.00
Pediatrics		0.0	1.7	N/A	0.6	N/A	4.8	N/A	0.0	N/A
Total Hospital		49.6	44.9	1.11	28.6	1.73	190.9	0.26	50.1	0.99
Average Length of Stay (Days)										
Adult Medical-Surgical		4.1	4.5	0.90	3.7	1.11	4.8	0.84	4.4	0.92
Obstetrics		2.1	2.4	0.87	2.0	1.05	2.5	0.85	2.2	0.95
Pediatrics		0.0	3.8	N/A	2.4	N/A	4.2	N/A	0.0	N/A
Total Hospital		4.1	4.9	0.85	4.2	0.98	5.2	0.80	4.4	0.95
Surgical Operations										
Inpatient		749	989	0.76	840	0.89	3,644	0.21	771	0.97
Outpatient		5,144	4,208	1.22	3,492	1.47	11,922	0.43	5,210	0.99
Inpatient as % of All Surgeries	<b>.</b>	12.7%	19.0%	0.67	19.4%	0.66	23.4%	0.54	12.9%	0.99
Outpatient Visits										
Non-Emergency Visits		344,360	131,799	2.61	137,645	2.50	419,931	0.82	331,701	1.04
Emergency Visits		24,497	16,822	1.46	15,585	1.57	42,605	0.57	25,412	0.96
Full-Time Equivalents (FTEs)										
Administrators		42.0	17.5	2.40	13.0	3.24	59.1	0.71	39.0	1.08
Nurses, Licensed		513.9	232.9	2.21	152.9	3.36	886.0	0.58	530.3	0.97
Ancillary Nursing Personnel		70.6	42.6	1.66	23.1	3.05	175.9	0.40	62.3	1.13
All Other Personnel		1,562.5	453.0	3.45	424.9	3.68	1,728.4	0.90	1,519.3	1.03
Total FTEs		2,188.9	746.0	2.93	613.9	3.57	2,849.5	0.77	2,150.9	1.02
FTEs per 100 Patient Census (A	Adjusted)					4.00		4.05		
Administrators		15.1	12.3	1.23	7.6	1.99	11.2	1.35	14.3	1.06
Nurses, Licensed		184.9	163.8	1.13	89.3	2.07	167.8	1.10	194.0	0.95
Ancillary Nursing Personnel		25.4	30.0	0.85	13.5	1.88	33.3	0.76	22.8	1.11
All Other Personnel		562.2	318.6	1.76	248.3	2.26	327.4	1.72	555.8	1.01
Total FTEs		787.6	524.6	1.50	358.8	2.20	539.8	1.46	786.9	1.00
Total Hospital:		Contract with:			care-certified S				Nursery:	_
Beds Set Up & Staffed	92	Health Maintenance	yes		verage Beds Us	ed	0	Bassi		6
Discharges	4,394	Organization (HMC	)) <sup>165</sup>	D	ischarges		0	Total l	Births	560

Total Hospital:	
Beds Set Up & Staffed	92
Discharges	4,394
Inpatient Days	18,116

Organization (HMO) Preferred Provider Organization (PPO)

Yes

Discharges Inpatient Days 0 Total Births 560 0 Newborn Days 954

# **057 Mayo Clinic Health System - La Crosse** La Crosse, WI 54601

·		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	68	3,584	14,613	58.9%	40.0	4.1
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	14	589	1,246	24.4%	3.4	2.1
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	8	195	2,057	70.4%	5.6	10.5
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	1	2	26	200	27.4%	0.5	7.7
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	3	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	42	0	42.0	Surgical Personnel	16	32	36.5
Physicians & Dentists	148	46	176.3	Radiological Services Personnel	33	31	56.0
Medical & Dental Residents	18	0	18.0	Respiratory Therapists	14	27	28.4
Dental Hygienists	0	0	0.0	Occupational Therapists	4	11	10.0
Registered Nurses	177	316	394.3	Occupational Therapy Assistants/Aides	1	1	1.8
Certified Nurse Midwives	6	0	6.0	Physical Therapists	16	12	19.8
Licensed Practical Nurses	26	30	46.8	Physical Therapy Assistants/Aides	7	9	11.6
Ancillary Nursing Personnel	22	113	70.6	Recreational Therapists	0	2	1.5
Physician Assistants	25	9	29.7	Dietitians & Nutritionists	6	4	7.6
Nurse Practitioners	28	16	38.5	Psychologists	3	2	4.6
Certified Registered Nurse Anesthetists	15	10	22.4	Social Workers	38	18	48.8
Clinical Nurse Specialists	6	0	6.0	All Other Health Professionals	347	125	426.3
Health Info Mgmt-Administrators/Technicians	42	3	44.4	All Other Personnel	383	106	452.7
Pharmacy Personnel	49	24	63.5				
Clinical Laboratory Personnel	43	15	53.9		Total 1,561	996	2,188.9

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

## 057 Mayo Clinic Health System - La Crosse

La Crosse, WI 54601			All GMS Ho	spitals	Analysis Ar	rea	Volume G	Group	FY 2023	vs. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	5B Value	Ratio	7 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$620,488,786	53.9%	48.2%	1.12	47.0%	1.15	48.7%	1.11	52.9%	1.02
Medical Assistance	\$112,978,149	9.8%	14.2%	0.69	10.2%	0.96	13.0%	0.76	10.2%	0.96
Commercial	\$355,149,593	30.9%	32.4%	0.95	34.4%	0.90	32.4%	0.95	31.7%	0.97
All Other	\$61,721,278	5.4%	5.2%	1.03	8.4%	0.64	5.9%	0.91	5.2%	1.04
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$459,770,660	40.0%	37.1%	1.08	34.0%	1.18	38.0%	1.05	39.6%	1.01
Medical Assistance	\$89,304,119	7.8%	11.2%	0.69	8.1%	0.95	10.4%	0.74	8.0%	0.97
Commercial	\$112,146,273	9.7%	14.9%	0.65	15.7%	0.62	15.8%	0.62	10.4%	0.93
Charity Care	\$5,274,805	0.5%	0.7%	0.63	1.1%	0.42	0.8%	0.57	0.4%	1.26
Bad Debt	\$11,592,053	1.0%	0.8%	1.19	0.9%	1.12	0.8%	1.30	0.7%	1.39
All Other	\$41,114,612	3.6%	3.1%	1.14	6.3%	0.57	3.4%	1.06	3.3%	1.08
Total Deductions	\$719,202,522	62.5%	67.9%	0.92	66.1%	0.95	69.2%	0.90	62.4%	1.00
Other Revenue & Net Gains of										
Other Revenue as % of Total		8.4%	6.4%	1.32	22.5%	0.37	7.4%	1.15	7.3%	1.16
Net Gains/Losses as % of N	let Income	63.6%	11.1%	5.75	110.0%	0.58	7.6%	8.41	280.3%	0.23
Expenses as % of Total Expe										
Salary/Fringe Benefits	\$275,495,810	59.6%	41.6%	1.43	54.1%	1.10	40.0%	1.49	60.6%	0.98
Supplies & Services	\$172,206,016	37.2%	52.7%	0.71	41.9%	0.89	54.9%	0.68	34.9%	1.07
Capital Component	\$14,796,452	3.2%	5.7%	0.56	4.0%	0.80	5.1%	0.63	4.5%	0.72
Fiscal Statistics	1									
Operating Margin (%)		1.8%	6.4%	0.28	-0.2%	N/A	5.8%	0.30	-1.0%	N/A
Total Hospital Net Income (	%)	4.7%	7.1%	0.66	2.0%	2.34	6.3%	0.75	0.6%	8.48
Return on Equity (%)	,	7.3%	3.1%	2.40	1.6%	4.54	4.7%	1.58	1.0%	7.17
Current Ratio		2.1	2.9	0.73	31.1	0.07	5.7	0.37	4.5	0.47
Days in Net Patient Account	ts Receivable	44.2	85.9	0.51	60.3	0.73	57.7	0.77	40.6	1.09
Average Payment Period		17.0	125.5	0.14	10.3	1.65	46.2	0.37	16.4	1.03
Equity Financing (%)		56.5%	57.8%	0.98	87.7%	0.64	72.7%	0.78	51.5%	1.10
Long-Term Debt to Equity R	atio	0.0	0.4	N/A	0.1	N/A	0.2	N/A	0.0	N/A
Times Interest Earned		1,633.0	12.0	135.71	12.7	128.59	12.2	133.42	1.6	1,002.29
Total Asset Turnover		1.5	0.4	3.56	0.8	1.92	0.7	2.06	1.8	0.83
Average Age of Plant (Years	s)	16.3	19.6	0.83	10.0	1.63	13.4	1.21	15.3	1.07
Increase (Decrease) Total N		4.2%	3.9%	1.06	-2.2%	N/A	3.5%	1.21	2.1%	2.04
Outpatient Gross Revenue		82.3%	67.6%	1.22	82.8%	0.99	62.1%	1.32	81.8%	1.01
Net Revenue Statistics	(10.00.00000000000000000000000000000000									
Inpatient Net Revenue per I	Discharge	\$19,850	\$19,469	1.02	\$19,060	1.04	\$22,156	0.90	\$17,649	1.12
Inpatient Net Revenue per I		\$4,858	\$3,859	1.26	\$4,078	1.19	\$4,083	1.19	\$4,089	1.19
Outpatient Net Revenue pe	- · ·	\$964	\$875	1.10	\$880	1.09	\$987	0.98	\$974	0.99
Income Stat		1	•	ssets	,	1		lities & Fun	d Balances	
Gross Patient Revenue (GPR)	\$1,150,337,806	Cash & Ca	sh Equivalents	00010	\$10,857	. : Curre	nt Liabilities			20,974,352
Less Deductions	\$719,202,522		t Receivables		\$52,239,371		Term Debt		Ψ.	\$0
Net Patient Revenue	\$431,135,284	Other Rece			\$2,842,411		Liabilities		<b>\$</b> 1 <sup>.</sup>	13,566,921
Plus Other Revenue	\$39,637,515	2.10111000			ψ <u>~,</u> Ο ι <u>~</u> , ΤΙΙ		total			34,541,273
Total Revenue	\$470,772,799	Land Build	lings & Equipme	nt (Net)	\$226,646,721				Ψι	.,011,210
Less Expenses	\$462,498,278	Other Asse		(1.101)	\$27,782,502		stricted Fund Ba	alance	\$17	74,980,589
Non-Operating Gains/Losses	\$14,456,467	0.110171000			ΨΞ.,,, υΞ,, υυΣ		icted Fund Bala			15,537,404
Net Income	\$22,730,988	Total Asset	'S		\$309,521,862		Liabilities & Fu			09,521,862
Hot moonic	Ψ22,100,300	10(017336)	.5		ψυσυ,υΖ 1,002	, iotali	LIADIIIIIOS & I UI	na Dalance	φυ	30,021,002

## 058 Marshfield Medical Center - Ladysmith

1200 Port Arthur Road Ladysmith, WI 54848 715-532-5561 Fiscal Year: 01/01 to 12/31

Type: GMS

Control:

Critical Access Hospital

Other Not-For-Profit

County: Rusk

Analysis Area: West Central (5A)

Volume Group: 2

		All GMS Ho	ospitals	Analysis 5A	Area	Volume G	roup	FY 2023 vs.	. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	51.4%	61.5%	0.84	56.8%	0.91	19.5%	2.64	9.1%	5.65
Obstetrics	0.0%	41.1%	N/A	34.7%	N/A	12.6%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	51.4%	61.6%	0.84	54.3%	0.95	19.6%	2.62	9.1%	5.65
Average Census (Patients)									
Adult Medical-Surgical	2.1	24.9	0.08	12.6	0.16	2.6	0.79	2.3	0.90
Obstetrics	0.0	5.0	N/A	2.6	N/A	0.5	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	2.1	44.9	0.05	18.5	0.11	2.9	0.71	2.3	0.90
Average Length of Stay (Days)									
Adult Medical-Surgical	4.2	4.5	0.93	4.3	0.99	3.6	1.17	4.2	1.02
Obstetrics	0.0	2.4	N/A	2.3	N/A	1.8	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	4.3	4.9	0.88	4.4	0.97	3.2	1.32	4.2	1.03
Surgical Operations									
Inpatient	0	989	N/A	358	N/A	169	N/A	0	N/A
Outpatient	782	4,208	0.19	2,715	0.29	1,744	0.45	685	1.14
Inpatient as % of All Surgeries	0.0%	19.0%	N/A	11.6%	N/A	8.9%	N/A	0.0%	N/A
Outpatient Visits					0.00	00.500			
Non-Emergency Visits	30,132	131,799	0.23	80,185	0.38	28,500	1.06	30,789	0.98
Emergency Visits	6,511	16,822	0.39	8,854	0.74	5,439	1.20	5,874	1.11
Full-Time Equivalents (FTEs)				40.4	0.40	5.0			
Administrators	2.0	17.5	0.11	10.4	0.19	5.9	0.34	2.0	1.00
Nurses, Licensed	35.3	232.9	0.15	132.4	0.27	39.4	0.90	32.4	1.09
Ancillary Nursing Personnel	6.0	42.6	0.14	20.9	0.29	6.0	1.00	8.0	0.75
All Other Personnel	54.0	453.0	0.12	273.9	0.20	78.1	0.69	57.4	0.94
Total FTEs	97.3	746.0	0.13	437.6	0.22	129.4	0.75	99.7	0.98
FTEs per 100 Patient Census (Adjusted)	4.0	40.0	0.40	40.0	0.07	00.0	0.40	0.4	0.04
Administrators	4.9	12.3	0.40	13.2	0.37	29.9	0.16	6.1	0.81
Nurses, Licensed	86.4	163.8	0.53	167.9	0.51	199.9	0.43	97.9	0.88
Ancillary Nursing Personnel	14.7	30.0	0.49	26.5	0.55	30.4	0.48	24.1	0.61
All Other Personnel	132.0	318.6	0.41	347.5	0.38	396.6	0.33	173.6	0.76
Total FTEs	237.9	524.6	0.45	555.1	0.43	656.8	0.36	301.7	0.79
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	Nursery:	

Beds Set Up & Staffed 4
Discharges 176
Inpatient Days 751

ontract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

Yes Yes dicare-certified Swing Beds: Average Beds Used Discharges Inpatient Days

Newborn N
2 Bassine
29 Total Bi
371 Newbor

Bassinets 0
Total Births 0
Newborn Days 0

## 058 Marshfield Medical Center - Ladysmith

Ladysmith, WI 54848

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	4	177	751	51.4%	2.1	4.2
Orthopedic	3	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	3	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	3	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		1	Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	F	ull-Time	Part-Time	FTE
Administrators/Assistant Administrators	2	0	2.0	Surgical Personnel		1	1	1.3
Physicians & Dentists	6	2	6.0	Radiological Services Personnel		4	4	6.2
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		0	2	0.7
Dental Hygienists	0	0	0.0	Occupational Therapists		1	0	1.0
Registered Nurses	24	14	30.3	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		1	1	1.8
Licensed Practical Nurses	1	0	1.0	Physical Therapy Assistants/Aides		1	0	1.0
Ancillary Nursing Personnel	5	6	6.0	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	3	1	3.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	1	0	1.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		16	4	16.9
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		3	0	3.0
Pharmacy Personnel	5	3	5.2					
Clinical Laboratory Personnel	11	0	11.0		Total	85	38	97.3

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

## 058 Marshfield Medical Center - Ladysmith

Selected Financial Statistics  Gross Revenue as % of Total Gross Patient Revenue  Medicare \$32,862,763  Medical Assistance \$10,990,112	FY 2023	Value		5A		2			
Gross Revenue as % of Total Gross Patient Revenue  Medicare \$32,862,763  Medical Assistance \$10,990,112		value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Medical Assistance \$10,990,112									
	53.6%	48.2%	1.11	51.7%	1.04	47.8%	1.12	56.7%	0.95
	17.9%	14.2%	1.26	12.2%	1.47	12.9%	1.39	17.9%	1.00
Commercial \$14,227,769	23.2%	32.4%	0.72	31.5%	0.74	35.2%	0.66	20.2%	1.15
All Other \$3,262,645	5.3%	5.2%	1.02	4.7%	1.14	4.2%	1.26	5.2%	1.02
Deductions as % of Total Gross Patient Revenue									
Medicare \$14,807,908	24.1%	37.1%	0.65	34.8%	0.69	28.9%	0.83	30.0%	0.80
Medical Assistance \$8,209,019	13.4%	11.2%	1.20	8.8%	1.51	8.0%	1.66	10.5%	1.27
Commercial \$3,925,892	6.4%	14.9%	0.43	10.5%	0.61	13.7%	0.47	5.5%	1.16
Charity Care \$89,631	0.1%	0.7%	0.20	0.4%	0.39	0.6%	0.26	0.3%	0.43
Bad Debt \$755,331	1.2%	0.8%	1.45	1.1%	1.08	0.8%	1.49	1.3%	0.92
All Other \$1,666,921	2.7%	3.1%	0.87	3.0%	0.89	5.2%	0.52	2.7%	1.00
Total Deductions \$29,454,701	48.0%	67.9%	0.71	58.7%	0.82	57.3%	0.84	50.5%	0.95
Other Revenue & Net Gains or Losses									
Other Revenue as % of Total Revenue	2.5%	6.4%	0.40	4.2%	0.61	2.9%	0.86	0.5%	5.26
Net Gains/Losses as % of Net Income	0.0%	11.1%	N/A	33.8%	N/A	7.9%	N/A	N/A	N/A
Expenses as % of Total Expenses									
Salary/Fringe Benefits \$14,392,878	42.2%	41.6%	1.01	48.8%	0.86	41.9%	1.01	44.7%	0.94
Supplies & Services \$17,487,700	51.3%	52.7%	0.97	46.5%	1.10	51.7%	0.99	52.3%	0.98
Capital Component \$2,226,411	6.5%	5.7%	1.14	4.7%	1.39	6.4%	1.02	3.0%	2.19
Fiscal Statistics									
Operating Margin (%)	-4.2%	6.4%	N/A	4.9%	N/A	12.9%	N/A	-10.5%	0.40
Total Hospital Net Income (%)	-4.2%	7.1%	N/A	7.2%	N/A	13.9%	N/A	-10.1%	0.42
Return on Equity (%)	0.0%	3.1%	N/A	1.3%	N/A	1.2%	N/A	-0.1%	0.54
Current Ratio	0.9	2.9	0.31	1.1	0.79	1.0	0.90	1.5	0.59
Days in Net Patient Accounts Receivable	3,097.6	85.9	36.05	210.1	14.74	442.3	7.00	4,514.2	0.69
Average Payment Period	7,694.4	125.5	61.30	460.7	16.70	1183.6	6.50	5,021.9	1.53
Equity Financing (%)	31.3%	57.8%	0.54	38.6%	0.81	33.2%	0.94	37.8%	0.83
Long-Term Debt to Equity Ratio	1.3	0.4	3.31	0.9	1.42	1.2	1.12	1.2	1.09
Times Interest Earned -	153,902.8	12.0	N/A	22.9	N/A	46.5	N/A	-24,481.7	6.29
Total Asset Turnover	0.0	0.4	0.03	0.2	0.06	0.1	0.14	0.0	1.29
Average Age of Plant (Years)	486.7	19.6	24.88	56.0	8.68	99.6	4.88	2,447.3	0.20
Increase (Decrease) Total Net Patient Revenue	19.2%	3.9%	4.88	7.4%	2.60	20.1%	0.96	-18.4%	N/A
Outpatient Gross Revenue (% of Total GPR)	94.9%	67.6%	1.40	76.6%	1.24	85.5%	1.11	93.0%	1.02
Net Revenue Statistics									
Inpatient Net Revenue per Discharge	\$15,271	\$19,469	0.78	\$17,024	0.90	\$16,973	0.90	\$15,071	1.01
Inpatient Net Revenue per Day	\$2,708	\$3,859	0.70	\$3,633	0.75	\$3,576	0.76	\$2,517	1.08
Outpatient Net Revenue per Visit	\$805	\$875	0.92	\$979	0.82	\$948	0.85	\$650	1.24
Income Statement		As	sets		: '	Liabili	ties & Fun	d Balances	
Gross Patient Revenue (GPR) \$61,343,289	Cash & Cas	sh Equivalents		-\$12,808,371	Curre	nt Liabilities		\$676	3,370,414
Less Deductions \$29,454,701		Receivables		\$270,627,028	Long-	Term Debt			2,290,701
Net Patient Revenue \$31,888,588	Other Rece			\$219,577,908	. •	Liabilities			,289,257
Plus Other Revenue \$833,267				, , ,		total			9,950,372
Total Revenue \$32,721,855	Land, Build	lings & Equipmen	nt (Net)	\$1,113,004,986	:			. , .	
Less Expenses \$34,106,989	Other Asse		` '	\$1,293,275,930	Unres	tricted Fund Ba	lance	\$903	3,727,111
Non-Operating Gains/Losses \$0						cted Fund Balaı			5,027,856
Net Income -\$1,385,134	Total Asset	s		\$2,883,677,481	: Total I	Liabilities & Fun	d Balance		3,677,483

## 309 Mercyhealth Hospital and Medical Center - Walworth

N 2950 State Road 67 Lake Geneva, WI 53147

262-245-0535

Fiscal Year: Type:

Control:

07/01 to 06/30

GMS Critical Access Hospital

Other Not-For-Profit

County: Analysis Area:

Walworth Southeastern (2A)

Volume Group:

		All GMS Ho	ospitals	Analysis Area		Volume Group		FY 2023 vs	. 2022
				2A		4			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	54.3%	61.5%	0.88	63.8%	0.85	42.9%	1.27	61.5%	0.88
Obstetrics	28.4%	41.1%	0.69	44.7%	0.02	20.5%	1.38	23.6%	1.21
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	44.6%	61.6%	0.72	63.4%	0.70	39.2%	1.14	48.9%	0.91
Average Census (Patients)									
Adult Medical-Surgical	7.1	24.9	0.28	22.9	0.31	9.2	0.77	8.0	0.88
Obstetrics	0.9	5.0	0.17	5.1	0.17	1.1	0.77	0.7	1.21
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	8.0	44.9	0.18	42.7	0.19	12.6	0.64	8.8	0.91
Average Length of Stay (Days)									
Adult Medical-Surgical	2.7	4.5	0.59	4.3	0.62	3.7	0.72	3.1	0.86
Obstetrics	2.2	2.4	0.90	2.3	0.94	2.0	1.08	1.8	1.19
Pediatrics	0.0	3.8	N/A	0.0	N/A	2.0	N/A	0.0	N/A
Total Hospital	2.7	4.9	0.55	4.5	0.60	3.8	0.71	2.9	0.91
Surgical Operations									
Inpatient	416	989	0.42	1,038	0.40	224	1.86	361	1.15
Outpatient	2,950	4,208	0.70	4,019	0.73	2,033	1.45	3,397	0.87
Inpatient as % of All Surgeries	12.4%	19.0%	0.65	20.5%	0.60	9.9%	1.25	9.6%	1.29
Outpatient Visits									
Non-Emergency Visits	155,771	131,799	1.18	117,094	1.33	77,115	2.02	160,725	0.97
Emergency Visits	9,814	16,822	0.58	18,746	0.52	11,550	0.85	10,629	0.92
Full-Time Equivalents (FTEs)									
Administrators	0.8	17.5	0.05	14.2	0.06	10.6	0.07	0.8	1.00
Nurses, Licensed	87.6	232.9	0.38	188.0	0.47	97.4	0.90	83.8	1.05
Ancillary Nursing Personnel	9.7	42.6	0.23	37.4	0.26	15.0	0.65	7.2	1.34
All Other Personnel	213.3	453.0	0.47	333.2	0.64	210.0	1.02	190.3	1.12
Total FTEs	311.4	746.0	0.42	572.8	0.54	333.0	0.94	282.1	1.10
FTEs per 100 Patient Census (Adjusted)									
Administrators	1.5	12.3	0.13	10.1	0.15	15.0	0.10	1.5	1.01
Nurses, Licensed	171.6	163.8	1.05	134.3	1.28	138.1	1.24	162.6	1.06
Ancillary Nursing Personnel	19.0	30.0	0.63	26.7	0.71	21.2	0.89	14.0	1.36
All Other Personnel	417.8	318.6	1.31	238.0	1.76	297.9	1.40	369.0	1.13
Total FTEs	609.9	524.6	1.16	409.2	1.49	472.2	1.29	547.1	1.11
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	Nursery:	

Yes

Yes

fotal Hospital:	
Beds Set Up & Staffed	18
Discharges	1,096
Inpatient Days	2,933

Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

Average Beds Used Discharges Inpatient Days

Bassinets 0 1 0 **Total Births** 139 0 Newborn Days 213

# 309 Mercyhealth Hospital and Medical Center - Walworth

Lake Geneva, WI 53147

·		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	13	957	2,577	54.3%	7.1	2.7
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	4	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	3	142	311	28.4%	0.9	2.2
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	4	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	2	13	45	6.2%	0.1	3.5
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	0	1	8.0	Surgical Personnel		3	3	3.8
Physicians & Dentists	22	23	31.7	Radiological Services Personnel		7	13	11.4
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		4	1	4.8
Dental Hygienists	0	0	0.0	Occupational Therapists		0	2	8.0
Registered Nurses	45	86	79.3	Occupational Therapy Assistants/Aides		0	1	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		2	5	4.5
Licensed Practical Nurses	2	5	4.5	Physical Therapy Assistants/Aides		1	1	1.9
Ancillary Nursing Personnel	8	6	9.7	Recreational Therapists		0	0	0.0
Physician Assistants	4	0	4.0	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	2	1	2.8	Psychologists		2	0	2.0
Certified Registered Nurse Anesthetists	1	4	1.0	Social Workers		1	0	1.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		18	51	36.3
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		58	62	81.8
Pharmacy Personnel	7	3	7.7					
Clinical Laboratory Personnel	9	7	11.2		Total	205	280	311.4

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

## 309 Mercyhealth Hospital and Medical Center - Walworth

Lake Geneva, WI 53147			All GMS Ho	spitals	Analysis /	Area	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	2A Value	Ratio	4 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total G	Fross Patient Revenue									
Medicare	\$112,195,683	43.6%	48.2%	0.90	53.0%	0.82	47.9%	0.91	42.2%	1.03
Medical Assistance	\$22,747,123	8.8%	14.2%	0.62	11.4%	0.78	13.8%	0.64	9.4%	0.94
Commercial	\$82,757,711	32.1%	32.4%	0.99	32.8%	0.98	33.5%	0.96	33.6%	0.96
All Other	\$39,845,712	15.5%	5.2%	2.96	2.8%	5.54	4.8%	3.25	14.7%	1.05
Deductions as % of Total Gros	s Patient Revenue									
Medicare	\$90,423,486	35.1%	37.1%	0.95	43.5%	0.81	33.7%	1.04	34.0%	1.03
Medical Assistance	\$19,132,008	7.4%	11.2%	0.66	9.4%	0.79	10.5%	0.71	7.9%	0.94
Commercial	\$43,383,070	16.8%	14.9%	1.13	15.9%	1.06	14.1%	1.20	17.2%	0.98
Charity Care	\$609,806	0.2%	0.7%	0.32	0.8%	0.29	0.6%	0.39	0.3%	0.68
Bad Debt	\$4,046,241	1.6%	0.8%	1.85	0.9%	1.75	1.0%	1.52	1.4%	1.10
All Other	\$25,824,521	10.0%	3.1%	3.20	1.8%	5.72	2.9%	3.42	8.6%	1.17
Total Deductions	\$183,419,132	71.2%	67.9%	1.05	72.2%	0.99	62.8%	1.13	69.5%	1.03
Other Revenue & Net Gains or										
Other Revenue as % of Total		27.7%	6.4%	4.32	4.3%	6.43	6.2%	4.44	26.8%	1.03
Net Gains/Losses as % of Ne	et Income	0.0%	11.1%	N/A	N/A	N/A	28.7%	N/A	6.9%	N/A
Expenses as % of Total Expens										
Salary/Fringe Benefits	\$26,895,241	28.4%	41.6%	0.68	38.8%	0.73	47.2%	0.60	26.2%	1.08
Supplies & Services	\$62,739,449	66.2%	52.7%	1.26	53.3%	1.24	46.1%	1.44	68.2%	0.97
Capital Component	\$5,111,515	5.4%	5.7%	0.94	7.9%	0.68	6.7%	0.81	5.6%	0.96
Fiscal Statistics			<del></del>							
Operating Margin (%)		7.6%	6.4%	1.19	9.2%	0.83	6.7%	1.13	8.6%	0.88
Total Hospital Net Income (%	)	7.6%	7.1%	1.07	8.1%	0.93	9.1%	0.83	9.2%	0.82
Return on Equity (%)	,	0.0%	3.1%	N/A	4.9%	N/A	4.6%	N/A	0.0%	N/A
Current Ratio		0.0	2.9	N/A	12.4	N/A	14.3	N/A	0.0	N/A
Days in Net Patient Accounts	Receivable	0.0	85.9	N/A	50.4	N/A	49.3	N/A	0.0	N/A
Average Payment Period		0.0	125.5	N/A	31.3	N/A	35.0	N/A	0.0	N/A
Equity Financing (%)		0.0%	57.8%	N/A	85.9%	N/A	57.4%	N/A	0.0%	N/A
Long-Term Debt to Equity Ra	tio	0.0	0.4	N/A	0.1	N/A	0.1	N/A	0.0	N/A
Times Interest Earned		7.7	12.0	0.64	8.8	0.87	16.7	0.46	9.3	0.82
Total Asset Turnover		0.0	0.4	N/A	0.6	N/A	0.5	N/A	0.0	N/A
Average Age of Plant (Years)		0.0	19.6	N/A	11.9	N/A	11.3	N/A	0.0	N/A
Increase (Decrease) Total Ne		-5.8%	3.9%	N/A	0.8%	N/A	3.0%	N/A	7.0%	N/A
Outpatient Gross Revenue (%		84.1%	67.6%	1.24	68.7%	1.22	82.2%	1.02	82.4%	1.02
Net Revenue Statistics	·						<del></del>	<del></del>		<del></del> .
Inpatient Net Revenue per Di	scharge	\$12,437	\$19,469	0.64	\$14,690	0.85	\$12,086	1.03	\$13,255	0.94
Inpatient Net Revenue per Da	•	\$4,605	\$3,859	1.19	\$3,206	1.44	\$3,093	1.49	\$4,388	1.05
Outpatient Net Revenue per \	•	\$390	\$875	0.45	\$746	0.52	\$740	0.53	\$396	0.99
Income State		;	*	sets	Ψίτο	:	· · ·		d Balances	0.00
Gross Patient Revenue (GPR)	\$257,546,230	Cash & Ca	sh Equivalents	55612		0 Curre	nt Liabilities	illes & Full	u Balalices	\$0
Less Deductions	\$183,419,132		: Receivables				Term Debt			\$0 \$0
Net Patient Revenue	\$74,127,098					, •	· Liabilities			\$0 \$0
Plus Other Revenue	\$28,374,023		Nanica		`		ototal			\$0
Total Revenue	\$102,501,122		lings & Equipmer	nt (Net)	· ·	\$0 : Sui.	notal .			φυ
Less Expenses	\$94,746,205			it (INCt)			stricted Fund Ba	lance		\$0
Non-Operating Gains/Losses	\$94,740,203 \$0		i.o		`		icted Fund Bala			\$0 \$0
Net Income	\$7,754,917		c				Liabilities & Fur			\$0 \$0
ING! IIICUIIIC	φ1,13 <del>4</del> ,911	TOTAL ASSET	3			po ; iotal	LIADIIILIES & FUI	iu Daianice		φU

## 059 Grant Regional Health Center

507 South Monroe Street Lancaster, WI 53813 608

Fiscal Year: Type:

01/01 to 12/31 GMS

County: Analysis Area: Grant Southern (1)

Volume Group: 3

incaster, WI 53813	71	Critical Access Hospital
8-723-2143	Control:	Other Not-For-Profit
	All GMS Hospitals	Analysis Area

		All GMS Ho	ospitals	Analysis Area		Volume Group		FY 2023 vs.	. 2022
				1		3			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	19.1%	61.5%	0.31	59.9%	0.32	32.8%	0.58	21.9%	0.87
Obstetrics	16.1%	41.1%	0.39	39.5%	0.02	18.9%	0.85	14.1%	1.14
Pediatrics	0.0%	67.0%	N/A	66.9%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	18.6%	61.6%	0.30	61.8%	0.30	35.7%	0.52	20.3%	0.92
Average Census (Patients)									
Adult Medical-Surgical	3.1	24.9	0.12	26.8	0.11	5.6	0.55	3.5	0.87
Obstetrics	0.8	5.0	0.16	4.5	0.18	8.0	0.98	0.7	1.14
Pediatrics	0.0	1.7	N/A	2.8	N/A	0.0	N/A	0.0	N/A
Total Hospital	3.9	44.9	0.09	55.6	0.07	8.1	0.49	4.3	0.92
Average Length of Stay (Days)									
Adult Medical-Surgical	4.1	4.5	0.90	4.5	0.90	3.8	1.07	4.1	0.99
Obstetrics	2.0	2.4	0.82	2.6	0.77	2.1	0.95	2.0	0.97
Pediatrics	0.0	3.8	N/A	4.6	N/A	0.0	N/A	0.0	N/A
Total Hospital	3.4	4.9	0.71	5.1	0.68	3.8	0.91	3.7	0.93
Surgical Operations									
Inpatient	83	989	0.08	948	0.09	135	0.62	72	1.15
Outpatient	1,646	4,208	0.39	4,423	0.37	1,616	1.02	1,439	1.14
Inpatient as % of All Surgeries	4.8%	19.0%	0.25	17.6%	0.27	7.7%	0.62	4.8%	1.01
Outpatient Visits									
Non-Emergency Visits	51,916	131,799	0.39	185,542	0.28	55,406	0.94	49,313	1.05
Emergency Visits	3,436	16,822	0.20	18,373	0.19	8,784	0.39	3,864	0.89
Full-Time Equivalents (FTEs)									
Administrators	5.0	17.5	0.29	18.2	0.27	10.8	0.46	5.0	1.00
Nurses, Licensed	73.3	232.9	0.31	281.6	0.26	65.3	1.12	70.9	1.03
Ancillary Nursing Personnel	7.5	42.6	0.18	39.5	0.19	8.4	0.89	6.8	1.11
All Other Personnel	160.7	453.0	0.35	649.6	0.25	151.7	1.06	155.7	1.03
Total FTEs	246.5	746.0	0.33	989.0	0.25	236.3	1.04	238.4	1.03
FTEs per 100 Patient Census (Adjusted)									
Administrators	15.2	12.3	1.23	11.4	1.33	21.5	0.71	16.9	0.90
Nurses, Licensed	222.6	163.8	1.36	176.3	1.26	129.7	1.72	239.0	0.93
Ancillary Nursing Personnel	22.8	30.0	0.76	24.8	0.92	16.8	1.36	22.9	1.00
All Other Personnel	487.6	318.6	1.53	406.7	1.20	301.4	1.62	525.0	0.93
Total FTEs	748.1	524.6	1.43	619.1	1.21	469.3	1.59	803.7	0.93
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	Nursery:	

Total Hospital:	
Beds Set Up & Staffed	21
Discharges	414
Inpatient Days	1,427

Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

Average Beds Used Yes Discharges Inpatient Days Yes

Bassinets 3 1 85 **Total Births** 149 894 Newborn Days 250

# **059 Grant Regional Health Center** Lancaster, WI 53813

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	16	274	1,117	19.1%	3.1	4.1
Orthopedic	5	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	5	0	0	0	0.0%	0.0	0.0
Hospice	2	0	3	16	0.0%	0.0	5.3
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	5	0	0	0	0.0%	0.0	0.0
Obstetrics	1	5	148	294	16.1%	0.8	2.0
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	5	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	5	0	5.0	Surgical Personnel		4	0	4.0
Physicians & Dentists	6	4	9.9	Radiological Services Personnel		1	9	8.5
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		1	1	2.1
Dental Hygienists	0	0	0.0	Occupational Therapists		2	0	2.0
Registered Nurses	44	26	61.1	Occupational Therapy Assistants/Aides		0	1	0.6
Certified Nurse Midwives	0	0	0.0	Physical Therapists		7	4	8.4
Licensed Practical Nurses	3	3	5.6	Physical Therapy Assistants/Aides		4	1	5.1
Ancillary Nursing Personnel	4	6	7.5	Recreational Therapists		0	0	0.0
Physician Assistants	3	0	3.0	Dietitians & Nutritionists		1	0	1.0
Nurse Practitioners	3	0	3.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	3	0	3.0	Social Workers		1	1	1.9
Clinical Nurse Specialists	0	1	0.7	All Other Health Professionals		19	5	21.8
Health Info Mgmt-Administrators/Technicians	4	1	4.7	All Other Personnel		44	31	61.6
Pharmacy Personnel	2	4	4.8					
Clinical Laboratory Personnel	8	1	9.0		Total	178	104	246.5

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

### 059 Grant Regional Health Center

059 Grant Regional Health Cen	iter		1	İ	l .		l			
Lancaster, WI 53813			All GMS Ho	spitals	Analysis Are	ea	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	1 Value	Ratio	3 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total										
Medicare	\$41,172,632	47.0%	48.2%	0.97	43.0%	1.09	50.4%	0.93	45.6%	1.03
Medical Assistance	\$10,785,355	12.3%	14.2%	0.87	12.2%	1.01	11.9%	1.03	12.2%	1.01
Commercial	\$33,921,632	38.7%	32.4%	1.19	35.7%	1.08	34.9%	1.11	40.4%	0.96
All Other	\$1,806,121	2.1%	5.2%	0.39	9.2%	0.22	2.7%	0.75	1.8%	1.12
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$19,670,369	22.4%	37.1%	0.61	33.3%	0.67	34.8%	0.64	21.3%	1.06
Medical Assistance	\$6,568,887	7.5%	11.2%	0.67	9.7%	0.77	8.4%	0.89	7.6%	0.98
Commercial	\$12,281,632	14.0%	14.9%	0.94	17.9%	0.78	13.4%	1.05	14.0%	1.00
Charity Care	\$288,094	0.3%	0.7%	0.45	0.6%	0.53	0.7%	0.48	0.4%	0.74
Bad Debt	\$627,621	0.7%	0.8%	0.84	0.9%	0.78	1.0%	0.75	0.9%	0.80
All Other	\$1,190,837	1.4%	3.1%	0.43	5.1%	0.27	1.9%	0.73	1.1%	1.22
Total Deductions	\$40,627,440	46.3%	67.9%	0.68	67.5%	0.69	60.1%	0.77	45.4%	1.02
Other Revenue & Net Gains of	4									
Other Revenue as % of Total		5.4%	6.4%	0.85	3.6%	1.50	3.7%	1.48	11.2%	0.48
Net Gains/Losses as % of N		52.8%	11.1%	4.77	53.3%	0.99	21.8%	2.43	N/A	N/A
Expenses as % of Total Expe		95.9.70					<del>.</del>	<del></del> . ! Y		
Salary/Fringe Benefits	\$28,375,299	58.6%	41.6%	1.41	45.0%	1.30	46.1%	1.27	60.1%	0.97
Supplies & Services	\$15,532,019	32.1%	52.7%	0.61	48.7%	0.66	46.6%	0.69	29.1%	1.10
Capital Component	\$4,519,538	9.3%	5.7%	1.62	6.4%	1.46	7.3%	1.28	10.7%	0.87
Fiscal Statistics	; 44,519,5561	9.5.70		! .02	0.4./0	!. <del></del>		!		0.01
Operating Margin (%)		2.7%	6.4%	0.42	3.7%	0.72	8.5%	0.31	10.4%	0.26
Total Hospital Net Income (	0/.)	5.5%	7.1%	0.42	7.7%	0.72	10.7%	0.51	5.9%	0.20
	70)				3.8%	0.72	2.9%			
Return on Equity (%) Current Ratio		3.6%	3.1%	1.18	3.0	1.44		1.25	3.6%	1.01
	ta Dagaiyabla	4.4	2.9	1.52			1.7	2.54	6.8	0.64
Days in Net Patient Accoun	is Receivable	43.4	85.9	0.51	65.9 98.2	0.66	136.5	0.32	50.0	0.87
Average Payment Period		33.5	125.5	0.27		0.34	286.0	0.12	34.8	0.96
Equity Financing (%)		53.6%	57.8%	0.93	50.5%	1.06	49.5%	1.08	51.0%	1.05
Long-Term Debt to Equity R	Ratio	0.8	0.4	1.96	0.4	1.83	0.6	1.23	0.9	0.89
Times Interest Earned		4.5	12.0	0.38	9.1	0.50	15.7	0.29	4.0	1.14
Total Asset Turnover		0.6	0.4	1.48	0.5	1.32	0.3	2.40	0.6	1.00
Average Age of Plant (Years		9.2	19.6	0.47	15.8	0.58	26.1	0.35	8.1	1.14
Increase (Decrease) Total N		8.8%	3.9%	2.24	7.9%	1.11	9.7%	0.91	9.7%	0.91
Outpatient Gross Revenue	(% of Total GPR)	88.4%	67.6%	1.31	64.7%	1.37	84.3%	1.05	86.4%	1.02
Net Revenue Statistics										
Inpatient Net Revenue per I	Discharge	\$16,780	\$19,469	0.86	\$21,761	0.77	\$14,823	1.13	\$17,931	0.94
Inpatient Net Revenue per I		\$3,703	\$3,859	0.96	\$4,214	88.0	\$3,524	1.05	\$3,687	1.00
Outpatient Net Revenue pe	r Visit	\$710	\$875	0.81	\$819	0.87	\$832	0.85	\$656	1.08
Income Stat	tement		As	ssets		-	Liabil	ities & Fun	d Balances	
Gross Patient Revenue (GPR)	\$87,685,738	Cash & Ca	sh Equivalents		\$6,620,249	Curre	nt Liabilities			1,133,870
Less Deductions	\$40,627,440		Receivables		\$5,598,777		Term Debt			2,435,702
Net Patient Revenue	\$47,058,298	Other Rece			\$2,698,259		Liabilities		Ψ02	\$0 \$0
Plus Other Revenue	\$2,706,198		5.145100		Ψ2,000,200		ototal		\$36	6,569,572
Total Revenue	\$49,764,496	Land Ruild	lings & Equipmer	nt (Net)	\$37,754,175	Eur	.co.cui		ΨΟ	,,000,01 Z
Less Expenses	\$48,426,856	Other Asse		it (INCL)	\$26,093,162	Unros	stricted Fund Ba	lance	¢Λ′	2,195,051
Non-Operating Gains/Losses	\$1,495,937	: Other Asse	,,,		Ψ20,030,102		icted Fund Bala			\$266,685
Net Income		Total Asset			\$78,764,622		Liabilities & Fur			
Net Income	\$2,833,577	Total Asset	5		φ10,104,022	Total	LIADIIIII <del>UU</del> S & FUI	iu Daiaiice	\$16	3,764,623

## 063 SSM Health St Mary's Hospital

700 South Park Street Madison, WI 53715 608-251-6100 Fiscal Year: Type:

Control:

01/01 to 12/31 GMS

General Medical & Surgical Religious Organization County: Analysis Area: Dane Southern (1)

Volume Group: 7

		All GMS H	ospitals	Analysis	Area	Volume G	Group	FY 2023 vs	s. 2022
				1		7			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	81.7%	61.5%	1.33	59.9%	1.36	75.8%	1.08	78.2%	1.05
Obstetrics	36.7%	41.1%	0.89	39.5%	0.44	51.5%	0.71	36.2%	1.01
Pediatrics	21.7%	67.0%	0.32	66.9%	0.32	55.6%	0.39	20.6%	1.05
Total Hospital	68.1%	61.6%	1.11	61.8%	1.10	70.4%	0.97	69.7%	0.98
Average Census (Patients)									
Adult Medical-Surgical	26.1	24.9	1.05	26.8	0.98	100.5	0.26	25.0	1.05
Obstetrics	17.2	5.0	3.44	4.5	3.82	13.4	1.29	17.0	1.01
Pediatrics	2.6	1.7	1.52	2.8	0.91	4.8	1.52	2.5	1.05
Total Hospital	256.8	44.9	5.72	55.6	4.62	190.9	1.35	260.7	0.99
Average Length of Stay (Days)									
Adult Medical-Surgical	5.5	4.5	1.20	4.5	1.21	4.8	1.13	5.3	1.04
Obstetrics	3.1	2.4	1.26	2.6	1.19	2.5	1.22	2.9	1.06
Pediatrics	3.1	3.8	0.83	4.6	0.68	4.2	0.76	2.5	1.25
Total Hospital	5.2	4.9	1.08	5.1	1.03	5.2	1.01	5.5	0.95
Surgical Operations									
Inpatient	4,700	989	4.75	948	4.96	3,644	1.29	4,560	1.03
Outpatient	4,940	4,208	1.17	4,423	1.12	11,922	0.41	4,929	1.00
Inpatient as % of All Surgeries	48.8%	19.0%	2.56	17.6%	2.76	23.4%	2.08	48.1%	1.01
Outpatient Visits									
Non-Emergency Visits	54,820	131,799	0.42	185,542	0.30	419,931	0.13	52,248	1.05
Emergency Visits	41,011	16,822	2.44	18,373	2.23	42,605	0.96	46,671	0.88
Full-Time Equivalents (FTEs)									
Administrators ` ´	31.2	17.5	1.78	18.2	1.71	59.1	0.53	26.7	1.17
Nurses, Licensed	713.1	232.9	3.06	281.6	2.53	886.0	0.80	751.2	0.95
Ancillary Nursing Personnel	0.0	42.6	N/A	39.5	N/A	175.9	N/A	0.0	N/A
All Other Personnel	839.7	453.0	1.85	649.6	1.29	1,728.4	0.49	858.9	0.98
Total FTEs	1,583.9	746.0	2.12	989.0	1.60	2,849.5	0.56	1,636.7	0.97
FTEs per 100 Patient Census (Adjusted)									
Administrators	8.0	12.3	0.65	11.4	0.70	11.2	0.71	6.6	1.21
Nurses, Licensed	181.9	163.8	1.11	176.3	1.03	167.8	1.08	185.1	0.98
Ancillary Nursing Personnel	0.0	30.0	N/A	24.8	N/A	33.3	N/A	0.0	N/A
All Other Personnel	214.3	318.6	0.67	406.7	0.53	327.4	0.65	211.7	1.01
Total FTEs	404.2	524.6	0.77	619.1	0.65	539.8	0.75	403.3	1.00
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	Nursery:	
Pada Cat I In 9 Stafford 277	Health Maintanana	•		verege Bede He	•	0	Doosi	•	20

Beds Set Up & Staffed 377
Discharges 17,949
Inpatient Days 93,718

ntract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

Yes Medicare-certified Swin
Average Beds Used
Discharges
Inpatient Days
Yes

Newborn Nursery:

0 Bassinets 30

0 Total Births 1,888

0 Newborn Days 2,977

## 063 SSM Health St Mary's Hospital

Madison, WI 53715

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	32	1,743	9,542	81.7%	26.1	5.5
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	4	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	1	12	303	950	21.7%	2.6	3.1
Obstetrics	1	47	2,059	6,294	36.7%	17.2	3.1
Psychiatric	1	20	977	5,240	71.8%	14.4	5.4
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	1	27	253	6,568	66.6%	18.0	26.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	1	201	12,378	59,163	80.6%	162.1	4.8
Neonatal Intensive/Intermediate Care	1	38	264	5,961	43.0%	16.3	22.6
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	23	16	31.2	Surgical Personnel	23	22	40.1
Physicians & Dentists	0	0	0.0	Radiological Services Personnel	29	44	60.2
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	15	13	21.5
Dental Hygienists	0	0	0.0	Occupational Therapists	3	18	14.9
Registered Nurses	353	520	713.1	Occupational Therapy Assistants/Aides	0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists	1	21	14.8
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides	2	0	2.0
Ancillary Nursing Personnel	0	0	0.0	Recreational Therapists	0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists	0	0	0.0
Nurse Practitioners	0	0	0.0	Psychologists	0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers	1	1	1.3
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals	84	248	208.5
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel	271	92	322.5
Pharmacy Personnel	31	44	54.8				
Clinical Laboratory Personnel	58	40	82.5	Т	otal 897	1,099	1,583.9

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

### 063 SSM Health St Mary's Hospital

063 SSM Health St Mary's Hosp	oital			,	•		•			
Madison, WI 53715			All GMS Ho	spitals	Analysis Are	ea	Volume Gı	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	1 Value	Ratio	7 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$960,226,532	55.4%	48.2%	1.15	43.0%	1.29	48.7%	1.14	55.4%	1.00
Medical Assistance	\$219,006,440	12.6%	14.2%	0.89	12.2%	1.04	13.0%	0.97	13.3%	0.95
Commercial	\$514,649,292	29.7%	32.4%	0.92	35.7%	0.83	32.4%	0.92	29.1%	1.02
All Other	\$39,543,718	2.3%	5.2%	0.44	9.2%	0.25	5.9%	0.39	2.1%	1.06
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$756,675,528	43.7%	37.1%	1.18	33.3%	1.31	38.0%	1.15	43.4%	1.01
Medical Assistance	\$186,118,844	10.7%	11.2%	0.96	9.7%	1.10	10.4%	1.03	10.7%	1.00
Commercial	\$189,831,851	11.0%	14.9%	0.73	17.9%	0.61	15.8%	0.69	10.3%	1.06
Charity Care	\$8,423,446	0.5%	0.7%	0.67	0.6%	0.78	0.8%	0.60	0.2%	2.07
Bad Debt	\$9,481,341	0.5%	0.8%	0.65	0.9%	0.60	0.8%	0.70	1.0%	0.53
All Other	\$22,723,167	1.3%	3.1%	0.42	5.1%	0.26	3.4%	0.39	1.1%	1.15
Total Deductions	\$1,173,254,177	67.7%	67.9%	1.00	67.5%	1.00	69.2%	0.98	66.8%	1.01
Other Revenue & Net Gains of										
Other Revenue as % of Tota		-16.0%	6.4%	N/A	3.6%	N/A	7.4%	N/A	-12.0%	1.34
Net Gains/Losses as % of N		39.8%	11.1%	3.60	53.3%	0.75	7.6%	5.26	N/A	N/A
Expenses as % of Total Expe										
Salary/Fringe Benefits	\$178,421,357	39.6%	41.6%	0.95	45.0%	0.88	40.0%	0.99	39.7%	1.00
Supplies & Services	\$253,934,535	56.4%	52.7%	1.07	48.7%	1.16	54.9%	1.03	55.3%	1.02
Capital Component	\$17,987,573	4.0%	5.7%	0.70	6.4%	0.63	5.1%	0.79	5.0%	0.80
Fiscal Statistics							<del>9</del> . 1 . / 9			
Operating Margin (%)		6.8%	6.4%	1.06	3.7%	1.81	5.8%	1.16	9.5%	0.71
Total Hospital Net Income (	%)	10.7%	7.1%	1.51	7.7%	1.40	6.3%	1.71	3.5%	3.06
Return on Equity (%)	,,,,	22.0%	3.1%	7.18	3.8%	5.76	4.7%	4.72	6.4%	3.45
Current Ratio		2.3	2.9	0.81	3.0	0.77	5.7	0.41	2.3	1.00
Days in Net Patient Account	s Receivable	53.1	85.9	0.62	65.9	0.81	57.7	0.92	56.9	0.93
Average Payment Period	is receivable	32.4	125.5	0.26	98.2	0.33	46.2	0.70	35.1	0.92
Equity Financing (%)		113.9%	57.8%	1.97	50.5%	2.25	72.7%	1.57	198.7%	0.57
Long-Term Debt to Equity R	atio	0.0	0.4	N/A	0.4	N/A	0.2	N/A	0.0	N/A
Times Interest Earned	auo	0.0	12.0	N/A	9.1	N/A	12.2	N/A	10,383.8	N/A
Total Asset Turnover		2.0	0.4	4.58	0.5	4.10	0.7	2.65	1.9	1.01
Average Age of Plant (Years	-1	26.0	19.6	1.33	15.8	1.64	13.4	1.94	20.7	1.26
Increase (Decrease) Total N		3.3%	3.9%	0.85	7.9%	0.42	3.5%	0.96	21.2%	0.16
Outpatient Gross Revenue (		35.0%			64.7%	0.42	62.1%	0.56	35.8%	
Net Revenue Statistics	(% OF TOTAL GEN)	33.070	67.6%	0.52	04.7 /0	0.54	04.170	0.50	33.070	0.98
Inpatient Net Revenue per [	Diochargo	\$20,994	\$19,469	1.08	¢24.764	0.96	\$22,156	0.95	¢24 202	0.99
•	•		' '		\$21,761				\$21,202	
Inpatient Net Revenue per I		\$4,050 \$2,042	\$3,859 \$875	1.05	\$4,214 \$819	0.96 2.46	\$4,083 \$987	0.99	\$3,849 \$1,947	1.05 1.03
Outpatient Net Revenue per		\$2,012	•	2.30	\$019	2.40		2.04		1.03
Income Stat		01-0-0-		ssets	<b>67.400</b>			ties & Fun	d Balances	0.70 500
Gross Patient Revenue (GPR)	\$1,733,425,982		sh Equivalents		\$7,130		nt Liabilities		\$38	3,679,562
Less Deductions	\$1,173,254,177		t Receivables		\$81,518,251		Term Debt		<b>^-</b>	\$0
Net Patient Revenue	\$560,171,805	Other Rece	eivables		\$2,182,305		Liabilities			3,064,940
Plus Other Revenue	-\$77,206,918			. (1)	<b>*</b>	Sub	ototal		-\$34	1,385,378
Total Revenue	\$482,964,887		lings & Equipmer	nt (Net)	\$125,561,576		<del> </del>		<b>.</b>	
Less Expenses	\$450,343,465	Other Asse	ets		\$37,534,774		stricted Fund Ba			1,189,414
Non-Operating Gains/Losses	\$21,564,400				40.40		icted Fund Bala			5,009,470
Net Income	\$54,185,822	Total Asset	S		\$246,804,036	Iotal	Liabilities & Fun	d Balance	\$246	6,804,036

## 061 UnityPoint Health - Meriter

202 South Park Street Madison, WI 53715 608-417-6000

Fiscal Year: Type:

01/01 to 12/31 GMS

County: Analysis Area: General Medical & Surgical

Dane Southern (1)

4,589

9,100

Volume Group: 7

Control: Other Not-For-Profit

		All GMS Ho	ospitals	Analysis	Area	Volume G	roup	FY 2023 v	s. 2022
				1		7			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	81.2%	61.5%	1.32	59.9%	1.35	75.8%	1.07	66.2%	1.23
Obstetrics	89.3%	41.1%	2.17	39.5%	1.02	51.5%	1.73	85.9%	1.04
Pediatrics	0.0%	67.0%	N/A	66.9%	N/A	55.6%	N/A	0.0%	N/A
Total Hospital	85.5%	61.6%	1.39	61.8%	1.38	70.4%	1.21	78.1%	1.09
Average Census (Patients)									
Adult Medical-Surgical	74.7	24.9	3.00	26.8	2.79	100.5	0.74	61.6	1.21
Obstetrics	40.2	5.0	8.02	4.5	8.90	13.4	3.01	38.6	1.04
Pediatrics	0.0	1.7	N/A	2.8	N/A	4.8	N/A	0.0	N/A
Total Hospital	226.5	44.9	5.04	55.6	4.07	190.9	1.19	207.8	1.09
Average Length of Stay (Days)									
Adult Medical-Surgical	3.1	4.5	0.67	4.5	0.67	4.8	0.63	4.6	0.66
Obstetrics	2.8	2.4	1.15	2.6	1.09	2.5	1.12	2.8	1.01
Pediatrics	0.0	3.8	N/A	4.6	N/A	4.2	N/A	0.0	N/A
Total Hospital	4.8	4.9	0.99	5.1	0.95	5.2	0.93	5.0	0.96
Surgical Operations									
Inpatient	1,959	989	1.98	948	2.07	3,644	0.54	1,545	1.27
Outpatient	9,789	4,208	2.33	4,423	2.21	11,922	0.82	8,554	1.14
Inpatient as % of All Surgeries	16.7%	19.0%	0.88	17.6%	0.94	23.4%	0.71	15.3%	1.09
Outpatient Visits									
Non-Emergency Visits	315,093	131,799	2.39	185,542	1.70	419,931	0.75	296,820	1.06
Emergency Visits	45,209	16,822	2.69	18,373	2.46	42,605	1.06	43,985	1.03
Full-Time Equivalents (FTEs)									
Administrators	32.0	17.5	1.83	18.2	1.75	59.1	0.54	32.0	1.00
Nurses, Licensed	781.1	232.9	3.35	281.6	2.77	886.0	0.88	762.7	1.02
Ancillary Nursing Personnel	154.8	42.6	3.63	39.5	3.91	175.9	0.88	132.2	1.17
All Other Personnel	1,530.2	453.0	3.38	649.6	2.36	1,728.4	0.89	1,538.1	0.99
Total FTEs	2,498.1	746.0	3.35	989.0	2.53	2,849.5	0.88	2,465.0	1.01
FTEs per 100 Patient Census (Adjusted)									
Administrators	6.3	12.3	0.51	11.4	0.55	11.2	0.56	6.8	0.93
Nurses, Licensed	153.2	163.8	0.94	176.3	0.87	167.8	0.91	161.2	0.95
Ancillary Nursing Personnel	30.4	30.0	1.01	24.8	1.23	33.3	0.91	27.9	1.09
All Other Personnel	300.1	318.6	0.94	406.7	0.74	327.4	0.92	325.1	0.92
Total FTEs	490.0	524.6	0.93	619.1	0.79	539.8	0.91	521.0	0.94
Total Hospital:	Contract with:			care-certified S			Newborn	Nursery:	
Beds Set Up & Staffed 265	Health Maintenance	e Vec	Α	verage Beds Us	ed	0	Bassi	nets	25

iotai Hospitai:	
Beds Set Up & Staffed	265
Discharges	17,155
Inpatient Days	82,674

Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

Yes Yes Average Beds Used 0 Bassinets Discharges 0 Total Births Inpatient Days 0 Newborn Days

# **061 UnityPoint Health - Meriter** Madison, WI 53715

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	2	92	8,922	27,266	81.2%	74.7	3.1
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	1	0	0	0	0.0%	0.0	0.0
Hospice	5	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	4	0	0	0	0.0%	0.0	0.0
Obstetrics	1	45	5,248	14,672	89.3%	40.2	2.8
Psychiatric	1	30	1,418	7,903	72.2%	21.7	5.6
Alcoholism/chemical dependency	2	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	1	14	298	4,146	81.1%	11.4	13.9
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	4	0	0	0	0.0%	0.0	0.0
Burn Care	4	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	4	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	1	40	2,436	12,179	83.4%	33.4	5.0
Neonatal Intensive/Intermediate Care	1	30	583	11,898	108.7%	32.6	20.4
Other Intensive Care	1	14	671	4,610	90.2%	12.6	6.9
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	32	0	32.0	Surgical Personnel		10	27	28.0
Physicians & Dentists	60	50	60.0	Radiological Services Personnel		27	44	51.6
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		4	29	22.0
Dental Hygienists	0	0	0.0	Occupational Therapists		10	32	27.9
Registered Nurses	216	772	759.3	Occupational Therapy Assistants/Aides		2	4	4.7
Certified Nurse Midwives	0	0	0.0	Physical Therapists		18	45	43.6
Licensed Practical Nurses	1	0	1.0	Physical Therapy Assistants/Aides		8	31	28.4
Ancillary Nursing Personnel	17	276	154.8	Recreational Therapists		0	0	0.0
Physician Assistants	0	7	0.0	Dietitians & Nutritionists		5	5	8.7
Nurse Practitioners	2	16	2.9	Psychologists		1	0	1.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		33	21	43.8
Clinical Nurse Specialists	15	4	17.9	All Other Health Professionals		191	207	303.1
Health Info Mgmt-Administrators/Technicians	1	0	1.0	All Other Personnel		501	431	736.3
Pharmacy Personnel	54	55	75.6					
Clinical Laboratory Personnel	16	20	29.0		Total	1,257	2,122	2,498.1

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

### 061 UnityPoint Health - Meriter

Madison, WI 53715			All GMS Ho	spitals	Analysis Are	ea	Volume G	Group	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	1 Value	Ratio	7 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$698,999,645	37.1%	48.2%	0.77	43.0%	0.86	48.7%	0.76	36.1%	1.03
Medical Assistance	\$324,129,718	17.2%	14.2%	1.21	12.2%	1.41	13.0%	1.32	17.2%	1.00
Commercial	\$796,754,774	42.3%	32.4%	1.31	35.7%	1.18	32.4%	1.31	43.4%	0.97
All Other	\$65,413,107	3.5%	5.2%	0.66	9.2%	0.38	5.9%	0.59	3.3%	1.04
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$532,719,468	28.3%	37.1%	0.76	33.3%	0.85	38.0%	0.74	28.3%	1.00
Medical Assistance	\$248,192,474	13.2%	11.2%	1.18	9.7%	1.35	10.4%	1.26	13.5%	0.98
Commercial	\$457,821,604	24.3%	14.9%	1.63	17.9%	1.36	15.8%	1.54	24.2%	1.01
Charity Care	\$13,314,672	0.7%	0.7%	0.97	0.6%	1.14	0.8%	0.88	0.5%	1.35
Bad Debt	\$12,149,235	0.6%	0.8%	0.76	0.9%	0.70	0.8%	0.83	0.8%	0.78
All Other	\$54,194,026	2.9%	3.1%	0.92	5.1%	0.57	3.4%	0.85	2.8%	1.03
Total Deductions	\$1,318,391,479	69.9%	67.9%	1.03	67.5%	1.04	69.2%	1.01	70.0%	1.00
Other Revenue & Net Gains o										
Other Revenue as % of Total		4.0%	6.4%	0.63	3.6%	1.11	7.4%	0.55	11.8%	0.34
Net Gains/Losses as % of N		75.7%	11.1%	6.84	53.3%	1.42	7.6%	10.00	199.7%	0.38
Expenses as % of Total Expenses		! 9.! ./				! : ! <del>: -</del>				
Salary/Fringe Benefits	\$275,144,529	47.9%	41.6%	1.15	45.0%	1.07	40.0%	1.20	48.1%	1.00
Supplies & Services	\$262,985,015	45.8%	52.7%	0.87	48.7%	0.94	54.9%	0.83	45.1%	1.02
Capital Component	\$35,937,520	6.3%	5.7%	1.09	6.4%	0.98	5.1%	1.23	6.7%	0.93
Fiscal Statistics	Ψ99,997,9201					0.50		!:49		0.50
Operating Margin (%)		2.8%	6.4%	0.44	3.7%	0.75	5.8%	0.48	3.0%	0.94
Total Hospital Net Income (9	<b>%</b> )	10.6%	7.1%	1.50	7.7%	1.39	6.3%	1.70	-3.2%	N/A
Return on Equity (%)	70)	7.1%	3.1%	2.33	3.8%	1.87	4.7%	1.53	-1.9%	N/A
Current Ratio		1.7	2.9	0.59	3.0	0.55	5.7	0.30	1.6	1.04
Days in Net Patient Account	s Possivable	41.7	85.9	0.39	65.9	0.63	57.7	0.30	39.9	1.04
	3 Neceivable	53.1	125.5	0.40	98.2	0.54	46.2	1.15	51.4	1.03
Average Payment Period		79.2%	57.8%	1.37	50.5%	1.57	72.7%	1.13	74.7%	1.06
Equity Financing (%)	otio				0.4	0.44				
Long-Term Debt to Equity R	allo	0.2	0.4	0.47			0.2	0.93	0.2	0.85
Times Interest Earned Total Asset Turnover		10.7 0.6	12.0	0.89	9.1	1.18	12.2	0.87	-1.3	N/A
		8.8	0.4	1.44	0.5	1.29	0.7	0.83	0.6	0.99
Average Age of Plant (Years			19.6	0.45	15.8	0.56	13.4	0.66	7.8	1.12
Increase (Decrease) Total N		13.3%	3.9%	3.38	7.9%	1.68	3.5%	3.84	9.5%	1.41
Outpatient Gross Revenue (	% of Total GPR)	55.6%	67.6%	0.82	64.7%	0.86	62.1%	0.89	56.1%	0.99
Net Revenue Statistics	· .	<b>045.074</b>	<b>#40.400</b>	0.00	004.704	0.70	000 450	0.70	<b>040.054</b>	0.00
Inpatient Net Revenue per D		\$15,974	\$19,469	0.82	\$21,761	0.73	\$22,156	0.72	\$16,251	0.98
Inpatient Net Revenue per D		\$3,315	\$3,859	0.86	\$4,214	0.79	\$4,083	0.81	\$3,221	1.03
Outpatient Net Revenue per	Visit	\$847	\$875	0.97	\$819	1.03	\$987	0.86	\$791	1.07
Income State				ssets		1	Liabil	ities & Fun	d Balances	
Gross Patient Revenue (GPR)	\$1,885,297,244		sh Equivalents		\$56,650,449	Curre	nt Liabilities		\$80	0,208,653
ess Deductions	\$1,318,391,479		Receivables		\$64,691,381	Eong-	Term Debt			3,780,000
Net Patient Revenue	\$566,905,765	Other Rece	eivables		\$5,654,243	Other	Liabilities		\$14	4,362,749
Plus Other Revenue	\$23,801,903					Sub	total		\$233	3,351,402
Total Revenue	\$590,707,669	Land, Build	lings & Equipmer	nt (Net)	\$280,889,605					
ess Expenses	\$574,067,064	Other Asse	ets		\$550,560,961	Unres	stricted Fund Ba	alance	\$759	9,254,615
						Doctri	icted Fund Bala	nce		3,250,697
Non-Operating Gains/Losses	\$51,703,476					, INCOUR	icieu Fullu Dala	anice	ΨC	3,200,001

## 064 UW Hospital and Clinics Authority

600 Highland Avenue Madison, WI 53792 608-263-6400

Fiscal Year: Type:

07/01 to 06/30 GMS

General Medical & Surgical

County: Analysis Area:

Dane Southern (1)

Volume Group:

		All GMS Hospitals		Analysis	Analysis Area		roup	FY 2023 vs	. 2022
				1		7			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	75.8%	61.5%	1.23	59.9%	1.26	75.8%	1.00	82.6%	0.92
Obstetrics	0.0%	41.1%	N/A	39.5%	N/A	51.5%	N/A	0.0%	N/A
Pediatrics	79.2%	67.0%	1.18	66.9%	1.18	55.6%	1.43	71.7%	1.10
Total Hospital	75.7%	61.6%	1.23	61.8%	1.22	70.4%	1.07	79.5%	0.95
Average Census (Patients)									
Adult Medical-Surgical	334.2	24.9	13.41	26.8	12.47	100.5	3.33	332.9	1.00
Obstetrics	0.0	5.0	N/A	4.5	N/A	13.4	N/A	0.0	N/A
Pediatrics	42.8	1.7	24.96	2.8	15.04	4.8	24.96	38.7	1.10
Total Hospital	510.6	44.9	11.37	55.6	9.19	190.9	2.68	504.9	1.01
Average Length of Stay (Days)									
Adult Medical-Surgical	5.7	4.5	1.26	4.5	1.27	4.8	1.19	5.9	0.98
Obstetrics	0.0	2.4	N/A	2.6	N/A	2.5	N/A	0.0	N/A
Pediatrics	4.8	3.8	1.26	4.6	1.04	4.2	1.15	4.7	1.02
Total Hospital	6.2	4.9	1.28	5.1	1.23	5.2	1.20	6.1	1.02
Surgical Operations									
Inpatient	8,497	989	8.59	948	8.97	3,644	2.33	8,091	1.05
Outpatient	40,501	4,208	9.63	4,423	9.16	11,922	3.40	37,742	1.07
Inpatient as % of All Surgeries	17.3%	19.0%	0.91	17.6%	0.98	23.4%	0.74	17.7%	0.98
Outpatient Visits									
Non-Emergency Visits	1,105,847	131,799	8.39	185,542	5.96	419,931	2.63	1,044,356	1.06
Emergency Visits	97,767	16,822	5.81	18,373	5.32	42,605	2.29	90,318	1.08
Full-Time Equivalents (FTEs)									
Administrators	173.0	17.5	9.90	18.2	9.48	59.1	2.93	168.0	1.03
Nurses, Licensed	2,750.1	232.9	11.81	281.6	9.77	886.0	3.10	2,459.7	1.12
Ancillary Nursing Personnel	422.0	42.6	9.90	39.5	10.67	175.9	2.40	410.7	1.03
All Other Personnel	7,304.9	453.0	16.13	649.6	11.24	1,728.4	4.23	7,014.8	1.04
Total FTEs	10,650.0	746.0	14.28	989.0	10.77	2,849.5	3.74	10,053.2	1.06
FTEs per 100 Patient Census (Adjusted)									
Administrators	13.0	12.3	1.06	11.4	1.14	11.2	1.16	13.4	0.97
Nurses, Licensed	207.2	163.8	1.27	176.3	1.18	167.8	1.23	195.9	1.06
Ancillary Nursing Personnel	31.8	30.0	1.06	24.8	1.28	33.3	0.95	32.7	0.97
All Other Personnel	550.3	318.6	1.73	406.7	1.35	327.4	1.68	558.6	0.99
Total FTEs	802.4	524.6	1.53	619.1	1.30	539.8	1.49	800.6	1.00
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	Nursery:	
Beds Set Up & Staffed 675	Health Maintenance			verage Beds Us		0	Bassi	•	0
D: 1 00.004		. Yes	_			•		B: #	•

Beds Set Up & Staffed 675 Discharges 29,991 Inpatient Days 186,384

Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

Yes

Yes

Average Beds Used Discharges Inpatient Days

Bassinets 0 0 **Total Births** 9 0 Newborn Days 0

## 064 UW Hospital and Clinics Authority

Madison, WI 53792

		Beds Set Up				Average	Average	
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay	
npatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)	
General Medical-Surgical								
Adult Medical-Surgical, Acute	1	441	21,233	121,986	75.8%	334.2	5.7	
Orthopedic	1	38	2,053	9,869	71.2%	27.0	4.8	
Rehabilitation & Physical Medicine	4	0	0	0	0.0%	0.0	0.0	
Hospice	5	0	0	0	0.0%	0.0	0.0	
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0	
Other Acute	5	0	0	0	0.0%	0.0	0.0	
Pediatric, acute	1	54	3,269	15,617	79.2%	42.8	4.8	
Obstetrics	4	0	0	0	0.0%	0.0	0.0	
Psychiatric	1	18	1,098	5,088	77.4%	13.9	4.6	
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0	
ICU/CCU								
Medical-Surgical Intensive Care	1	31	488	11,773	104.0%	32.3	24.1	
Cardiac Intensive Unit	1	7	79	1,008	39.5%	2.8	12.8	
Pediatric Intensive Care	1	21	288	5,057	66.0%	13.9	17.6	
Burn Care	1	11	338	3,396	84.6%	9.3	10.0	
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0	
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0	
Neonatal Intensive/Intermediate Care	1	26	191	5,741	60.5%	15.7	30.1	
Other Intensive Care	1	18	606	5,989	91.2%	16.4	9.9	
Subacute care	5	0	0	0	0.0%	0.0	0.0	
Other inpatient	1	10	157	860	23.6%	2.4	5.5	

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	173	0	173.0	Surgical Personnel	88	27	105.6
Physicians & Dentists	0	0	0.0	Radiological Services Personnel	223	95	276.3
Medical & Dental Residents	766	0	766.0	Respiratory Therapists	126	50	152.4
Dental Hygienists	0	0	0.0	Occupational Therapists	38	31	52.5
Registered Nurses	1,858	1,234	2,634.7	Occupational Therapy Assistants/Aides	5	3	6.9
Certified Nurse Midwives	1	1	2.4	Physical Therapists	89	84	134.8
Licensed Practical Nurses	1	1	1.8	Physical Therapy Assistants/Aides	6	3	8.0
Ancillary Nursing Personnel	202	591	422.0	Recreational Therapists	36	76	61.0
Physician Assistants	0	2	1.5	Dietitians & Nutritionists	50	34	60.2
Nurse Practitioners	5	4	7.7	Psychologists	7	4	9.2
Certified Registered Nurse Anesthetists	57	11	65.5	Social Workers	66	22	80.1
Clinical Nurse Specialists	35	4	38.1	All Other Health Professionals	789	240	885.6
Health Info Mgmt-Administrators/Technicians	212	19	225.7	All Other Personnel	3,300	533	3,584.0
Pharmacy Personnel	178	90	225.1				
Clinical Laboratory Personnel	261	62	297.5		Total 8,867	3,338	10,650.0

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### **064 UW Hospital and Clinics Authority**

Madison, WI 53792	<b>,</b>		All GMS Hos	spitals	Analysis Are	а	Volume Group		FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	1 Value	Ratio	7 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$2,919,226,961	37.1%	48.2%	0.77	43.0%	0.86	48.7%	0.76	35.9%	1.03
Medical Assistance	\$793,618,555	10.1%	14.2%	0.71	12.2%	0.83	13.0%	0.78	9.6%	1.05
Commercial	\$2,938,499,192	37.3%	32.4%	1.15	35.7%	1.05	32.4%	1.15	39.7%	0.94
All Other	\$1,218,107,311	15.5%	5.2%	2.96	9.2%	1.68	5.9%	2.62	14.7%	1.05
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$2,273,629,692	28.9%	37.1%	0.78	33.3%	0.87	38.0%	0.76	28.0%	1.03
Medical Assistance	\$607,435,527	7.7%	11.2%	0.69	9.7%	0.79	10.4%	0.74	7.3%	1.06
Commercial	\$1,544,164,335	19.6%	14.9%	1.32	17.9%	1.10	15.8%	1.24	21.6%	0.91
Charity Care	\$61,434,389	0.8%	0.7%	1.07	0.6%	1.26	0.8%	0.97	0.9%	0.88
Bad Debt	\$82,187,110	1.0%	0.8%	1.23	0.9%	1.14	0.8%	1.35	0.7%	1.49
All Other	\$623,475,034	7.9%	3.1%	2.53	5.1%	1.56	3.4%	2.35	7.5%	1.06
Total Deductions	\$5,192,326,087	66.0%	67.9%	0.97	67.5%	0.98	69.2%	0.95	65.9%	1.00
Other Revenue & Net Gains o										
Other Revenue as % of Total		0.8%	6.4%	0.12	3.6%	0.22	7.4%	0.11	0.7%	1.09
Net Gains/Losses as % of N		61.6%	11.1%	5.56	53.3%	1.16	7.6%	8.14	737.0%	0.08
Expenses as % of Total Expenses										
Salary/Fringe Benefits	\$1,065,880,262	40.7%	41.6%	0.98	45.0%	0.91	40.0%	1.02	37.7%	1.08
Supplies & Services	\$1,373,660,697	52.4%	52.7%	1.00	48.7%	1.08	54.9%	0.96	54.2%	0.97
Capital Component	\$179,695,291	6.9%	5.7%	1.19	6.4%	1.08	5.1%	1.35	8.1%	0.85
Fiscal Statistics	,						9			
Operating Margin (%)		2.9%	6.4%	0.46	3.7%	0.78	5.8%	0.50	4.1%	0.72
Total Hospital Net Income (9	%)	7.3%	7.1%	1.02	7.7%	0.95	6.3%	1.16	-0.7%	N/A
Return on Equity (%)	,,,,	4.9%	3.1%	1.59	3.8%	1.28	4.7%	1.05	-0.3%	N/A
Current Ratio		2.9	2.9	1.00	3.0	0.95	5.7	0.51	2.5	1.17
Days in Net Patient Account	s Receivable	51.9	85.9	0.60	65.9	0.79	57.7	0.90	52.2	0.99
Average Payment Period	o recorrabio	62.2	125.5	0.50	98.2	0.63	46.2	1.35	80.2	0.78
Equity Financing (%)		54.8%	57.8%	0.95	50.5%	1.08	72.7%	0.75	44.3%	1.24
Long-Term Debt to Equity R	atio	0.5	0.4	1.20	0.4	1.12	0.2	2.39	0.5	0.88
Times Interest Earned	allo	7.1	12.0	0.59	9.1	0.78	12.2	0.58	0.5	15.17
Total Asset Turnover		0.6	0.4	1.49	0.5	1.34	0.7	0.86	0.5	1.22
Average Age of Plant (Years	•1	9.6	19.6	0.49	15.8	0.61	13.4	0.00	11.1	0.87
Increase (Decrease) Total N		11.9%	3.9%	3.01	7.9%	1.49	3.5%	3.42	3.0%	4.00
Outpatient Gross Revenue (					64.7%					1.03
	% of Iolai GPR)	59.7%	67.6%	0.88	04.7%	0.92	62.1%	0.96	58.2%	1.03
Net Revenue Statistics	Nigoborgo	<b>#22.024</b>	¢40.460	171	¢04.764	1 55	<b>#22.456</b>	1 50	\$31.919	1.06
Inpatient Net Revenue per D		\$33,821	\$19,469	1.74	\$21,761	1.55	\$22,156	1.53	* - ,	1.06
Inpatient Net Revenue per D		\$5,189	\$3,859	1.34	\$4,214	1.23	\$4,083	1.27	\$5,019	1.03
Outpatient Net Revenue per		\$1,450	\$875	1.66	\$819	1.77	\$987	1.47	\$1,305	1.11
Income State				sets				ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$7,869,452,020		sh Equivalents		\$580,790,097		nt Liabilities			5,953,035
Less Deductions	\$5,192,326,087		Receivables		\$380,508,241		Term Debt			,331,569
Net Patient Revenue	\$2,677,125,933	Other Rece	eivables		\$24,462,112		Liabilities		· ·	,340,255
Plus Other Revenue	\$21,116,044					Sub	total		\$1,908	3,624,859
Total Revenue	\$2,698,241,978		lings & Equipmen	ıt (Net)	\$1,088,141,571					
Less Expenses	\$2,619,236,250	Other Asse	ts		\$2,152,241,634		stricted Fund Ba			7,518,796
Non-Operating Gains/Losses	\$126,549,393	:				Restr	icted Fund Balaı	nce		5,034,998
Net Income	\$205,555,121	Total Asset	S		\$4,226,143,655	Total	Liabilities & Fun	d Balance	\$4,226	6,143,655

## 178 Froedtert Holy Family Memorial

2300 Western Ave Manitowoc, WI 54220 920-320-2011

Discharges

Inpatient Days

1,790

7,171

Fiscal Year: 7/01 to 06/30

Type: GMS

Control:

General Medical & Surgical

Other Not-For-Profit

County: Analysis Area:

0

0

**Total Births** 

Newborn Days

94

199

Manitowoc Northeastern (4)

Volume Group:

	i	1							
		All GMS Ho	ospitals	Analysis Area		Volume G	roup	FY 2023 vs. 2022	
				4		4			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	37.2%	61.5%	0.60	54.9%	0.68	42.9%	0.87	47.4%	0.78
Obstetrics	7.6%	41.1%	0.19	36.7%	0.02	20.5%	0.37	5.1%	1.49
Pediatrics	0.0%	67.0%	N/A	19.4%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	33.9%	61.6%	0.55	53.2%	0.64	39.2%	0.86	39.2%	0.86
Average Census (Patients)									
Adult Medical-Surgical	14.1	24.9	0.57	24.8	0.57	9.2	1.53	16.6	0.85
Obstetrics	0.8	5.0	0.15	4.3	0.18	1.1	0.69	0.7	1.14
Pediatrics	0.0	1.7	N/A	0.4	N/A	0.0	N/A	0.0	N/A
Total Hospital	19.6	44.9	0.44	44.4	0.44	12.6	1.56	22.7	0.86
Average Length of Stay (Days)									
Adult Medical-Surgical	4.0	4.5	0.89	4.0	1.00	3.7	1.08	4.7	0.85
Obstetrics	2.3	2.4	0.96	2.4	0.97	2.0	1.15	2.0	1.17
Pediatrics	0.0	3.8	N/A	2.9	N/A	2.0	N/A	0.0	N/A
Total Hospital	4.0	4.9	0.83	4.3	0.94	3.8	1.06	3.9	1.04
Surgical Operations									
Inpatient	475	989	0.48	829	0.57	224	2.12	381	1.25
Outpatient	2,211	4,208	0.53	6,019	0.37	2,033	1.09	2,112	1.05
Inpatient as % of All Surgeries	17.7%	19.0%	0.93	12.1%	1.46	9.9%	1.78	15.3%	1.16
Outpatient Visits									
Non-Emergency Visits	108,895	131,799	0.83	197,548	0.55	77,115	1.41	109,998	0.99
Emergency Visits	9,325	16,822	0.55	18,660	0.50	11,550	0.81	10,356	0.90
Full-Time Equivalents (FTEs)									
Administrators	25.0	17.5	1.43	19.4	1.29	10.6	2.36	29.0	0.86
Nurses, Licensed	85.9	232.9	0.37	276.2	0.31	97.4	0.88	83.0	1.04
Ancillary Nursing Personnel	14.5	42.6	0.34	44.0	0.33	15.0	0.97	14.6	0.99
All Other Personnel	262.3	453.0	0.58	479.5	0.55	210.0	1.25	263.8	0.99
Total FTEs	387.7	746.0	0.52	819.1	0.47	333.0	1.16	390.4	0.99
FTEs per 100 Patient Census (Adjusted)									
Administrators	30.4	12.3	2.47	10.2	3.00	15.0	2.02	27.8	1.09
Nurses, Licensed	104.6	163.8	0.64	144.4	0.72	138.1	0.76	79.6	1.31
Ancillary Nursing Personnel	17.6	30.0	0.59	23.0	0.77	21.2	0.83	14.0	1.26
All Other Personnel	319.2	318.6	1.00	250.7	1.27	297.9	1.07	253.0	1.26
Total FTEs	471.8	524.6	0.90	428.2	1.10	472.2	1.00	374.4	1.26
Total Hospital:	Contract with:		Med	icare-certified S	wing Beds:		Newborn	Nursery:	
Beds Set Up & Staffed 58	Health Maintenance			verage Beds Us		0	Bassi		6
Dil 4 700	0 : 1: (1114	、 Yes		··		0	T-4-11		0.4

Yes

Yes

Organization (HMO)

Organization (PPO)

Preferred Provider

Discharges

Inpatient Days

# **178 Froedtert Holy Family Memorial** Manitowoc, WI 54220

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	38	1,275	5,158	37.2%	14.1	4.0
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	3	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	2	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	10	120	279	7.6%	8.0	2.3
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	1	10	395	1,734	47.5%	4.8	4.4
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	2	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	25	0	25.0	Surgical Personnel		7	1	7.6
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		19	13	28.7
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		3	4	5.2
Dental Hygienists	0	0	0.0	Occupational Therapists		5	4	6.9
Registered Nurses	55	52	84.9	Occupational Therapy Assistants/Aides		0	2	0.9
Certified Nurse Midwives	0	0	0.0	Physical Therapists		8	4	10.5
Licensed Practical Nurses	1	0	1.0	Physical Therapy Assistants/Aides		6	2	7.3
Ancillary Nursing Personnel	10	15	14.5	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		1	3	1.6
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		2	1	2.6
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		38	37	57.4
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		71	81	103.0
Pharmacy Personnel	9	1	9.0					
Clinical Laboratory Personnel	12	9	16.3		Total	276	233	387.7

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 178 Froedtert Holy Family Memorial

Medical Assistance \$35, Commercial \$82, All Other \$8, Deductions as % of Total Gross Patient Re	nt Revenue 554,536 888,657 580,883 210,109	FY 2023 55.6% 12.6%	Value	Ratio	4 Value	Datia	4			
Medicare \$158, Medical Assistance \$35, Commercial \$82, All Other \$8,  Deductions as % of Total Gross Patient Reference \$158,	554,536 888,657 580,883				Value	Ratio	Value	Ratio	FY 2022	Ratio
Medical Assistance \$35, Commercial \$82, All Other \$8, Deductions as % of Total Gross Patient Re	888,657 580,883									
Commercial \$82, All Other \$8, Deductions as % of Total Gross Patient Ro	580,883	12.6%	48.2%	1.15	48.2%	1.15	47.9%	1.16	54.5%	1.02
All Other \$8,  Deductions as % of Total Gross Patient Re		12.070	14.2%	0.89	12.5%	1.01	13.8%	0.91	12.3%	1.02
Deductions as % of Total Gross Patient R	210.109	29.0%	32.4%	0.89	33.9%	0.85	33.5%	0.86	28.5%	1.02
		2.9%	5.2%	0.55	5.4%	0.53	4.8%	0.60	4.6%	0.62
	evenue									
Medicare \$124,	301,573	43.6%	37.1%	1.18	37.4%	1.16	33.7%	1.30	41.2%	1.06
Medical Assistance \$31,	289,380	11.0%	11.2%	0.98	10.1%	1.08	10.5%	1.04	10.3%	1.06
Commercial \$40,	957,022	14.4%	14.9%	0.96	15.8%	0.91	14.1%	1.02	14.4%	1.00
Charity Care \$1,	186,805	0.4%	0.7%	0.57	0.5%	0.78	0.6%	0.68	0.2%	1.89
	463,553	1.6%	0.8%	1.85	0.8%	2.01	1.0%	1.51	1.5%	1.02
	713,715	1.3%	3.1%	0.42	3.5%	0.37	2.9%	0.44	3.1%	0.42
	912,048	72.2%	67.9%	1.06	68.2%	1.06	62.8%	1.15	70.7%	1.02
Other Revenue & Net Gains or Losses										
Other Revenue as % of Total Revenue		6.1%	6.4%	0.95	3.6%	1.68	6.2%	0.98	2.8%	2.20
Net Gains/Losses as % of Net Income		67.8%	11.1%	6.12	14.6%	4.64	28.7%	2.36	1.1%	63.68
Expenses as % of Total Expenses							<del></del>			
	604,960	45.9%	41.6%	1.10	43.1%	1.07	47.2%	0.97	52.5%	0.87
	434,385	49.1%	52.7%	0.93	50.8%	0.97	46.1%	1.06	44.3%	1.11
	515,509	5.0%	5.7%	0.87	6.2%	0.81	6.7%	0.75	3.2%	1.58
Fiscal Statistics	9.0,0001						9:1:/3		<del></del>	!
Operating Margin (%)		-7.2%	6.4%	N/A	10.1%	N/A	6.7%	N/A	-31.4%	0.23
Total Hospital Net Income (%)		-26.3%	7.1%	N/A	11.6%	N/A	9.1%	N/A	-31.8%	0.82
Return on Equity (%)		-70.1%	3.1%	N/A	7.9%	N/A	4.6%	N/A	-57.4%	1.22
Current Ratio		0.7	2.9	0.26	6.2	0.12	14.3	0.05	1.9	0.40
Days in Net Patient Accounts Receivable		28.3	85.9	0.33	54.4	0.52	49.3	0.57	20.6	1.38
Average Payment Period		10.1	125.5	0.08	44.2	0.23	35.0	0.29	24.0	0.42
Equity Financing (%)		88.9%	57.8%	1.54	79.9%	1.11	57.4%	1.55	84.0%	1.06
Long-Term Debt to Equity Ratio		0.0	0.4	0.06	0.1	0.15	0.1	0.18	0.0	2.92
Times Interest Earned		0.0	12.0	N/A	18.0	N/A	16.7	N/A	0.0	N/A
Total Asset Turnover		3.1	0.4	7.36	0.7	4.71	0.5	6.39	1.8	1.74
Average Age of Plant (Years)		2.3	19.6	0.12	11.5	0.20	11.3	0.21	1.1	2.04
Increase (Decrease) Total Net Patient Re	Wentie	-16.3%	3.9%	N/A	3.8%	N/A	3.0%	N/A	-11.0%	1.48
Outpatient Gross Revenue (% of Total G		75.3%	67.6%	1.11	75.5%	1.00	82.2%	0.92	79.5%	0.95
Net Revenue Statistics	!!!!		07.070		7.3.370	1.00	02.270	0.92		0.95
Inpatient Net Revenue per Discharge		\$13,032	\$19,469	0.67	\$14,714	0.89	\$12,086	1.08	\$11,289	1.15
Inpatient Net Revenue per Day		\$3,146	\$3,859	0.82	\$3,218	0.98	\$3,093	1.02	\$3,112	1.01
Outpatient Net Revenue per Visit		\$511	\$875	0.58	\$732	0.70	\$740	0.69	\$627	0.82
		; ;			Ψ132	: 0.70				0.02
Income Statement	005 004 405	C 0 C-		sets	¢4 004 40E			ties & Fun	d Balances	200.464
	285,234,185		sh Equivalents		\$1,904,425		nt Liabilities			2,392,161
	205,912,048		Receivables		\$6,148,015	. •	Term Debt			\$538,569
	579,322,137	Other Rece	eivables		\$1,023,632		Liabilities			\$57,270
	\$5,157,607			-4 (NI-4)	#00 007 07 t	Sub	total		\$2	2,988,000
	84,479,744		lings & Equipmen	ıt (Net)	\$22,337,074	i		1	***	074 000
	890,554,854	Other Asse	īS		-\$4,554,146		tricted Fund Ba			3,871,000
•	\$12,763,890	·			400.070.07		cted Fund Balar			3,804,000
Net Income -	\$18,839,000	Total Asset	S		\$26,859,000	; Iotal I	Liabilities & Fun	d Balance	\$26	6,859,000

### 067 Aurora Medical Center - Bay Area

3003 University Drive Marinette, WI 54143 715-735-6621

Fiscal Year: Type:

01/01 to 12/31 GMS

Analysis Area: General Medical & Surgical

County: Marinette Northeastern (4)

Volume Group:

Control: Other Not-For-Profit

		All GMS Hospitals		Analysis Area		Volume Group		FY 2023 vs	s. 2022
				4		5			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	46.2%	61.5%	0.75	54.9%	0.84	54.8%	0.84	61.0%	0.76
Obstetrics	19.6%	41.1%	0.48	36.7%	0.04	34.5%	0.57	28.6%	0.68
Pediatrics	0.0%	67.0%	N/A	19.4%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	41.7%	61.6%	0.68	53.2%	0.78	59.6%	0.70	52.2%	0.80
Average Census (Patients)									
Adult Medical-Surgical	17.6	24.9	0.70	24.8	0.71	15.8	1.11	25.0	0.70
Obstetrics	1.4	5.0	0.27	4.3	0.32	2.9	0.47	2.0	0.68
Pediatrics	0.0	1.7	N/A	0.4	N/A	0.0	N/A	0.0	N/A
Total Hospital	23.0	44.9	0.51	44.4	0.52	29.6	0.77	33.9	0.68
Average Length of Stay (Days)									
Adult Medical-Surgical	3.6	4.5	0.80	4.0	0.89	4.2	0.87	4.9	0.74
Obstetrics	2.1	2.4	0.87	2.4	0.87	2.3	0.91	2.0	1.04
Pediatrics	0.0	3.8	N/A	2.9	N/A	0.0	N/A	0.0	N/A
Total Hospital	3.7	4.9	0.77	4.3	0.87	4.4	0.85	5.2	0.71
Surgical Operations									
Inpatient	291	989	0.29	829	0.35	409	0.71	290	1.00
Outpatient	2,215	4,208	0.53	6,019	0.37	2,735	0.81	2,187	1.01
Inpatient as % of All Surgeries	11.6%	19.0%	0.61	12.1%	0.96	13.0%	0.89	11.7%	0.99
Outpatient Visits									
Non-Emergency Visits	80,259	131,799	0.61	197,548	0.41	92,528	0.87	81,207	0.99
Emergency Visits	20,188	16,822	1.20	18,660	1.08	17,976	1.12	20,264	1.00
Full-Time Equivalents (FTEs)									
Administrators	12.0	17.5	0.69	19.4	0.62	12.7	0.94	10.0	1.20
Nurses, Licensed	174.7	232.9	0.75	276.2	0.63	137.2	1.27	147.6	1.18
Ancillary Nursing Personnel	48.3	42.6	1.13	44.0	1.10	29.9	1.62	42.5	1.14
All Other Personnel	289.9	453.0	0.64	479.5	0.60	239.1	1.21	283.3	1.02
Total FTEs	524.8	746.0	0.70	819.1	0.64	418.9	1.25	483.4	1.09
FTEs per 100 Patient Census (Adjusted)									
Administrators	8.7	12.3	0.70	10.2	0.85	10.9	0.79	6.2	1.40
Nurses, Licensed	126.1	163.8	0.77	144.4	0.87	117.7	1.07	91.1	1.39
Ancillary Nursing Personnel	34.9	30.0	1.16	23.0	1.52	25.6	1.36	26.2	1.33
All Other Personnel	209.4	318.6	0.66	250.7	0.84	205.0	1.02	174.8	1.20
Total FTEs	379.1	524.6	0.72	428.2	0.89	359.2	1.06	298.3	1.27
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	Nursery:	
Reds Set Up & Staffed 55	Health Maintenance	Δ		verage Rede He	•	Λ	Racci	•	11

iotai Hospitai:	
Beds Set Up & Staffed	55
Discharges	2,254
Inpatient Days	8,380

Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

Yes

Yes

Average Beds Used Discharges Inpatient Days

0 Bassinets 11 0 **Total Births** 196 0 Newborn Days 384

### 067 Aurora Medical Center - Bay Area

Marinette, WI 54143

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	38	1,770	6,411	46.2%	17.6	3.6
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	7	239	501	19.6%	1.4	2.1
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	1	10	234	1,468	40.2%	4.0	6.3
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	1	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	12	0	12.0	Surgical Personnel		7	8	12.1
Physicians & Dentists	21	10	22.2	Radiological Services Personnel		28	17	35.7
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		4	12	11.6
Dental Hygienists	0	0	0.0	Occupational Therapists		0	0	0.0
Registered Nurses	85	99	152.9	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		0	0	0.0
Licensed Practical Nurses	5	5	8.9	Physical Therapy Assistants/Aides		1	1	2.0
Ancillary Nursing Personnel	18	65	48.3	Recreational Therapists		0	0	0.0
Physician Assistants	1	0	1.0	Dietitians & Nutritionists		2	0	2.0
Nurse Practitioners	9	1	9.9	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	3	0	3.0	Social Workers		1	0	1.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		21	15	23.4
Health Info Mgmt-Administrators/Technicians	16	1	16.9	All Other Personnel		75	57	109.8
Pharmacy Personnel	12	10	15.5					
Clinical Laboratory Personnel	18	19	28.2		Total	345	325	524.8

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

### 067 Aurora Medical Center - Bay Area

Selected Financial Statistics Gross Revenue as % of Total Gross Patient Reve			All GMS Hospitals		Analysis Area		Volume Group		FY 2023 vs. 2022	
	FY 2023	Value	Ratio	4 Value	Ratio	5 Value	Ratio	FY 2022	Ratio	
Gross Revenue as % or rotal Gross Patient Reve	enue									
Medicare \$277,818,224	4 58.0%	48.2%	1.20	48.2%	1.20	51.3%	1.13	58.2%	1.00	
Medical Assistance \$64,461,579	9 13.5%	14.2%	0.95	12.5%	1.08	15.3%	0.88	13.4%	1.00	
Commercial \$90,953,744	4 19.0%	32.4%	0.59	33.9%	0.56	29.5%	0.64	19.1%	0.99	
All Other \$45,633,99	1. 9.5%	5.2%	1.82	5.4%	1.75	3.8%	2.50	9.3%	1.02	
<b>Deductions as % of Total Gross Patient Revenue</b>										
Medicare \$234,421,672	2 49.0%	37.1%	1.32	37.4%	1.31	39.7%	1.23	48.7%	1.00	
Medical Assistance \$56,791,059	9 11.9%	11.2%	1.06	10.1%	1.17	12.1%	0.98	11.8%	1.01	
Commercial \$54,735,588	8 11.4%	14.9%	0.77	15.8%	0.72	13.1%	0.87	10.5%	1.08	
Charity Care \$2,731,15	1. 0.6%	0.7%	0.78	0.5%	1.07	0.8%	0.70	0.7%	0.82	
Bad Debt \$5,473,253	3 1.1%	0.8%	1.35	0.8%	1.47	1.2%	0.96	1.0%	1.10	
All Other \$32,926,789	9. 6.9%	3.1%	2.20	3.5%	1.95	2.2%	3.07	6.6%	1.04	
Total Deductions \$387,079,512		67.9%	1.19	68.2%	1.19	69.2%	1.17	79.4%	1.02	
Other Revenue & Net Gains or Losses										
Other Revenue as % of Total Revenue	1.8%	6.4%	0.28	3.6%	0.49	3.8%	0.47	1.0%	1.76	
Net Gains/Losses as % of Net Income	10.2%	11.1%	0.92	14.6%	0.70	15.2%	0.67	N/A	N/A	
Expenses as % of Total Expenses										
Salary/Fringe Benefits \$43,384,28	1 42.2%	41.6%	1.02	43.1%	0.98	40.1%	1.05	40.5%	1.04	
Supplies & Services \$50,794,62	7 49.4%	52.7%	0.94	50.8%	0.97	54.4%	0.91	50.7%	0.98	
Capital Component \$8,606,350	6. 8.4%	5.7%	1.46	6.2%	1.36	5.5%	1.53	8.8%	0.95	
Fiscal Statistics										
Operating Margin (%)	-10.0%	6.4%	N/A	10.1%	N/A	5.0%	N/A	-14.5%	0.69	
Total Hospital Net Income (%)	-11.2%	7.1%	N/A	11.6%	N/A	5.8%	N/A	-8.2%	1.36	
Return on Equity (%)	-5.9%	3.1%	N/A	7.9%	N/A	2.3%	N/A	-4.2%	1.39	
Current Ratio	5.3	2.9	1.84	6.2	0.86	2.8	1.89	7.0	0.76	
Days in Net Patient Accounts Receivable	50.0	85.9	0.58	54.4	0.92	86.5	0.58	57.8	0.86	
Average Payment Period	34.0	125.5	0.27	44.2	0.77	128.9	0.26	35.1	0.97	
Equity Financing (%)	52.3%	57.8%	0.91	79.9%	0.65	62.5%	0.84	51.0%	1.03	
Long-Term Debt to Equity Ratio	0.8	0.4	1.92	0.1	5.13	0.3	2.46	0.7	1.07	
Times Interest Earned	-4.2	12.0	N/A	18.0	N/A	12.9	N/A	-2.2	1.92	
Total Asset Turnover	0.5	0.4	1.25	0.7	0.80	0.4	1.35	0.5	1.09	
Average Age of Plant (Years)	5.6	19.6	0.28	11.5	0.49	21.5	0.26	4.2	1.32	
Increase (Decrease) Total Net Patient Revenue	-4.9%	3.9%	N/A	3.8%	N/A	0.2%	N/A	-11.0%	0.45	
Outpatient Gross Revenue (% of Total GPR)	81.6%	67.6%	1,21	75.5%	1.08	74.2%	1.10	77.0%	1.06	
Net Revenue Statistics										
Inpatient Net Revenue per Discharge	\$10,998	\$19,469	0.56	\$14,714	0.75	\$12,524	0.88	\$12,286	0.90	
Inpatient Net Revenue per Day	\$2,669	\$3,859	0.69	\$3,218	0.83	\$2,770	0.96	\$2,146	1.24	
Outpatient Net Revenue per Visit	\$722	\$875	0.82	\$732	0.99	\$766	0.94	\$711	1.01	
Income Statement		As	sets		: '	Liabili	ties & Fun	d Balances		
Gross Patient Revenue (GPR) \$478,867	,540   Cash & Ca	ash Equivalents		\$32,460,457	Curre	nt Liabilities		\$9	9,032,648	
Less Deductions \$387,079		Net Patient Receivables		\$12,563,723	Long-	Term Debt			,100,000	
Net Patient Revenue \$91,788		Other Receivables		\$342,571		Liabilities			,662,658	
Plus Other Revenue \$1,676						total			3,795,306	
Total Revenue \$93,464		dings & Equipmer	nt (Net)	\$125,776,861	:				,	
Less Expenses \$102,785			. ,	\$4,532,793	Unres	tricted Fund Ba	lance	\$91	1,881,098	
Non-Operating Gains/Losses -\$1,053		Othor Assots			Restricted Fund Balance			•	\$0	
Titori Oporating Camor Lococo William William							d Balance		5,676,404	

### 069 Marshfield Medical Center

611 St Joseph Avenue Marshfield, WI 54449 715-387-1713 Fiscal Year: Type: 01/01 to 12/31

GMS General Medical & Surgical County: Wood Analysis Area: North (

North Central (6)

Bassinets

Total Births

Newborn Days

8

967

1,714

Volume Group: 7

5-387-1713	Control:	Other Not-For-Profit

		All GMS Hospitals		Analysis Area		Volume Group		FY 2023 vs. 2022	
			·	6		7			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	82.1%	61.5%	1.34	56.9%	1.44	75.8%	1.08	84.5%	0.97
Obstetrics	70.6%	41.1%	1.72	33.7%	0.27	51.5%	1.37	51.5%	1.37
Pediatrics	67.9%	67.0%	1.01	64.1%	1.06	55.6%	1.22	63.4%	1.07
Total Hospital	80.4%	61.6%	1.31	51.1%	1.58	70.4%	1.14	84.7%	0.95
Average Census (Patients)									
Adult Medical-Surgical	121.6	24.9	4.88	14.9	8.18	100.5	1.21	125.9	0.97
Obstetrics	9.2	5.0	1.83	3.0	3.03	13.4	0.69	7.7	1.19
Pediatrics	9.5	1.7	5.55	2.6	3.71	4.8	5.55	10.1	0.94
Total Hospital	181.8	44.9	4.05	28.6	6.35	190.9	0.95	188.9	0.96
Average Length of Stay (Days)									
Adult Medical-Surgical	5.2	4.5	1.14	4.7	1.11	4.8	1.07	5.9	0.88
Obstetrics	3.3	2.4	1.37	2.4	1.40	2.5	1.33	2.9	1.14
Pediatrics	3.1	3.8	0.82	4.1	0.75	4.2	0.74	3.1	0.99
Total Hospital	5.6	4.9	1.15	4.1	1.35	5.2	1.08	6.1	0.91
Surgical Operations									
Inpatient	3,775	989	3.82	1,050	3.59	3,644	1.04	4,215	0.90
Outpatient	17,201	4,208	4.09	4,075	4.22	11,922	1.44	17,879	0.96
Inpatient as % of All Surgeries	18.0%	19.0%	0.95	20.5%	0.88	23.4%	0.77	19.1%	0.94
Outpatient Visits									
Non-Emergency Visits	433,367	131,799	3.29	89,194	4.86	419,931	1.03	502,662	0.86
Emergency Visits	27,063	16,822	1.61	12,167	2.22	42,605	0.64	24,211	1.12
Full-Time Equivalents (FTEs)									
Administrators	9.0	17.5	0.51	21.2	0.42	59.1	0.15	8.0	1.13
Nurses, Licensed	1,057.5	232.9	4.54	219.5	4.82	886.0	1.19	1,025.2	1.03
Ancillary Nursing Personnel	110.5	42.6	2.59	62.9	1.76	175.9	0.63	112.3	0.98
All Other Personnel	2,209.5	453.0	4.88	424.5	5.20	1,728.4	1.28	2,366.8	0.93
Total FTEs	3,386.5	746.0	4.54	728.1	4.65	2,849.5	1.19	3,512.3	0.96
FTEs per 100 Patient Census (Adjusted)									
Administrators	1.5	12.3	0.12	16.3	0.09	11.2	0.13	1.3	1.14
Nurses, Licensed	170.9	163.8	1.04	168.3	1.02	167.8	1.02	163.9	1.04
Ancillary Nursing Personnel	17.9	30.0	0.60	48.2	0.37	33.3	0.54	17.9	1.00
All Other Personnel	357.2	318.6	1.12	325.5	1.10	327.4	1.09	378.3	0.94
Total FTEs	547.4	524.6	1.04	558.3	0.98	539.8	1.01	561.4	0.98
Total Hospital:	Contract with:	Medicare-certified Swing Beds:			Newborn Nursery:				

iotai Hospitai:		Contract with:		Medicare-certified Swing Beds:	
Beds Set Up & Staffed	226	Health Maintenance	.,	Average Beds Used	0
Discharges	11,862	Organization (HMO)	Yes	Discharges	0
Inpatient Days	66,359	Preferred Provider Organization (PPO)	Yes	Inpatient Days	0

### 069 Marshfield Medical Center

Marshfield, WI 54449

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	148	8,572	44,370	82.1%	121.6	5.2
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	1	7	181	2,493	97.6%	6.8	13.8
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	1	14	1,123	3,470	67.9%	9.5	3.1
Obstetrics	1	13	1,009	3,351	70.6%	9.2	3.3
Psychiatric	2	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	2	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	1	20	629	6,878	94.2%	18.8	10.9
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	1	6	93	1,373	62.7%	3.8	14.8
Burn Care	2	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	1	18	255	4,424	67.3%	12.1	17.3
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	9	0	9.0	Surgical Personnel	59	19	69.2
Physicians & Dentists	204	161	247.3	Radiological Services Personnel	92	19	102.1
Medical & Dental Residents	101	0	101.0	Respiratory Therapists	30	26	43.3
Dental Hygienists	0	0	0.0	Occupational Therapists	10	11	15.4
Registered Nurses	789	321	940.4	Occupational Therapy Assistants/Aides	0	2	1.3
Certified Nurse Midwives	3	0	3.0	Physical Therapists	18	11	24.7
Licensed Practical Nurses	3	5	4.9	Physical Therapy Assistants/Aides	2	2	2.9
Ancillary Nursing Personnel	87	114	110.5	Recreational Therapists	0	1	0.2
Physician Assistants	30	15	35.1	Dietitians & Nutritionists	5	5	7.5
Nurse Practitioners	62	25	73.9	Psychologists	7	3	9.5
Certified Registered Nurse Anesthetists	24	11	24.5	Social Workers	8	4	9.5
Clinical Nurse Specialists	10	1	10.8	All Other Health Professionals	481	251	565.7
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel	619	186	679.9
Pharmacy Personnel	97	32	111.4				
Clinical Laboratory Personnel	1	0	1.0		Total 2,905	1,281	3,386.5

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 069 Marshfield Medical Center

Marshfield, WI 54449			All GMS Hosp		Analysis Are	а	Volume Gr	oup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	6 Value	Ratio	7 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$1,189,426,461	51.4%	48.2%	1.07	51.9%	0.99	48.7%	1.05	51.1%	1.00
Medical Assistance	\$327,880,587	14.2%	14.2%	1.00	13.6%	1.04	13.0%	1.09	13.8%	1.02
Commercial	\$681,381,111	29.4%	32.4%	0.91	28.8%	1.02	32.4%	0.91	29.8%	0.99
All Other	\$116,917,859	5.0%	5.2%	0.97	5.7%	0.88	5.9%	0.85	5.3%	0.96
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$838,199,141	36.2%	37.1%	0.98	38.3%	0.95	38.0%	0.95	35.9%	1.01
Medical Assistance	\$253,749,554	11.0%	11.2%	0.98	10.8%	1.02	10.4%	1.05	10.6%	1.03
Commercial	\$247,757,953	10.7%	14.9%	0.72	10.2%	1.05	15.8%	0.68	9.9%	1.08
Charity Care	\$9,755,464	0.4%	0.7%	0.58	0.5%	0.88	0.8%	0.52	0.5%	0.87
Bad Debt	\$21,690,038	0.9%	0.8%	1.11	0.7%	1.40	0.8%	1.21	0.5%	1.83
All Other	\$68,821,992	3.0%	3.1%	0.95	3.7%	0.80	3.4%	0.88	3.5%	0.85
Total Deductions	\$1,439,974,142	62.2%	67.9%	0.92	64.1%	0.97	69.2%	0.90	60.9%	1.02
Other Revenue & Net Gains o							<del></del>			
Other Revenue as % of Total		1.0%	6.4%	0.16	3.3%	0.31	7.4%	0.14	1.0%	1.01
Net Gains/Losses as % of N		0.0%	11.1%	N/A	43.0%	N/A	7.6%	N/A	0.0%	N/A
Expenses as % of Total Expen						: : : :				
Salary/Fringe Benefits	\$340,920,672	36.5%	41.6%	0.88	38.8%	0.94	40.0%	0.91	37.5%	0.97
Supplies & Services	\$563,118,222;	60.3%	52.7%	1.15	56.2%	1.07	54.9%	1.10	59.5%	1.01
Capital Component	\$29,206,008	3.1%	5.7%	0.54	4.9%	0.64	5.1%	0.62	3.0%	1.06
Fiscal Statistics							9. 1 /9			!
Operating Margin (%)		-5.5%	6.4%	N/A	1.4%	N/A	5.8%	N/A	-9.3%	0.59
Total Hospital Net Income (%	6)	-5.5%	7.1%	N/A	2.5%	N/A	6.3%	N/A	-9.3%	0.59
Return on Equity (%)	0)	-1.7%	3.1%	N/A	0.6%	N/A	4.7%	N/A	-2.6%	0.64
Current Ratio		0.9	2.9	0.31	1.0	0.86	5.7	0.16	1.5	0.59
Days in Net Patient Account	s Receivable	112.8	85.9	1.31	174.2	0.65	57.7	1.96	140.9	0.80
Average Payment Period	3 receivable	272.9	125.5	2.17	378.0	0.72	46.2	5.91	160.3	1.70
Equity Financing (%)		31.3%	57.8%	0.54	34.7%	0.90	72.7%	0.43	37.8%	0.83
Long-Term Debt to Equity R	atio	1.3	0.4	3.31	1.1	1.14	0.2	6.58	1.2	1.09
Times Interest Earned	allo	-93,542.4	12.0	N/A	5.7	N/A	12.2	N/A	0.0	N/A
Total Asset Turnover		0.3	0.4	0.72	0.2	1.39	0.7	0.42	0.0	1.08
Average Age of Plant (Years	.\	34.6	19.6	1.77	39.8	0.87	13.4	2.57	34.2	1.00
Increase (Decrease) Total N		2.2%	3.9%	0.56	3.0%	0.74	3.5%	0.64	9.9%	0.23
Outpatient Gross Revenue (	% of lotal GPR)	70.2%	67.6%	1.04	73.4%	0.96	62.1%	1.13	69.7%	1.01
Net Revenue Statistics Inpatient Net Revenue per D	Nicoborgo	<b></b>	¢40.460	1 17	¢16 040	1.40	<b>#22.456</b>	1.02	<u></u> ተጋጋ በፀ፫	1.02
		\$22,775	\$19,469 \$3,859	1.17 1.04	\$16,243	1.40	\$22,156	1.03	\$22,085	1.03
Inpatient Net Revenue per D Outpatient Net Revenue per		\$4,013 \$1,363	\$3,639 \$875		\$3,215	1.25	\$4,083	0.98	\$3,573	1.12
		\$1,362		1.56	\$1,234	1.10	\$987	1.38	\$1,177	1.16
Income State				sets	<b>*</b> 40.000.074			ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$2,315,606,018		sh Equivalents		-\$12,808,371		nt Liabilities			3,370,414
Less Deductions	\$1,439,974,142		Receivables		\$270,627,028	. •	Term Debt			2,290,701
Net Patient Revenue	\$875,631,876			\$219,577,908		Liabilities			1,289,257	
Plus Other Revenue	\$9,064,012				<b>A.</b> 440 004 000	Sub	total		\$1,979	9,950,372
Total Revenue	\$884,695,888		lings & Equipmen	nt (Net)	\$1,113,004,986		<b></b>		<b>.</b>	
Less Expenses	\$933,244,902	Other Assets			\$1,293,275,930	Unrestricted Fund Balance			3,727,111	
Non-Operating Gains/Losses	\$0						icted Fund Balaı			5,027,856
Net Income	-\$48,549,014	Total Asset	S		\$2,883,677,481	Total	Liabilities & Fun	d Balance	\$2,883	3,677,483

### 070 Mile Bluff Medical Center

1050 Division Street Mauston, WI 53948 608-847-6161

Fiscal Year: Type:

10/01 to 09/30

GMS General Medical & Surgical County: Analysis Area: Juneau North Central (6)

Volume Group:

Control:	Other Not-For-Prof
Control.	Other Not-For-Froi

		All GMS I	Hospitals	Analysis 6	Area	Volume G 3	iroup	FY 2023 v	/s. 2022
Selected Utilization Statistics	FY 2023	3 Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	46.29	61.5%	0.75	56.9%	0.81	32.8%	1.41	61.4%	0.75
Obstetrics	23.89		0.58	33.7%	0.02	18.9%	1.26	28.1%	0.85
Pediatrics	0.0%		N/A	64.1%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	42.5%		0.69	51.1%	0.83	35.7%	1.19	55.9%	0.76
Average Census (Patients)				1					
Adult Medical-Surgical	6.		0.28	14.9	0.47	5.6	1.24	9.2	0.75
Obstetrics	0.		0.14	3.0	0.24	0.8	0.87	8.0	0.85
Pediatrics	0.		N/A	2.6	N/A	0.0	N/A	0.0	N/A
Total Hospital	7.	6 44.9	0.17	28.6	0.27	8.1	0.95	10.1	0.76
Average Length of Stay (Days)									
Adult Medical-Surgical	3.	7 4.5	0.82	4.7	0.80	3.8	0.98	4.0	0.93
Obstetrics	1.		0.69	2.4	0.71	2.1	0.80	1.9	0.90
Pediatrics	0.	0 3.8	N/A	4.1	N/A	0.0	N/A	0.0	N/A
Total Hospital	2.	7 4.9	0.56	4.1	0.65	3.8	0.71	3.6	0.74
Surgical Operations									
Inpatient	25		0.25	1,050	0.24	135	1.86	258	0.97
Outpatient	1,85		0.44	4,075	0.45	1,616	1.15	1,645	1.13
Inpatient as % of All Surgeries	11.9%	6 19.0%	0.63	20.5%	0.58	7.7%	1.55	13.6%	0.88
Outpatient Visits									
Non-Emergency Visits	174,76		1.33	89,194	1.96	55,406	3.15	180,936	0.97
Emergency Visits	8,36	16,822	0.50	12,167	0.69	8,784	0.95	8,614	0.97
Full-Time Equivalents (FTEs)					4.50				
Administrators	33.		1.93	21.2	1.59	10.8	3.12	38.6	0.87
Nurses, Licensed	87.		0.38	219.5	0.40	65.3	1.34	89.6	0.98
Ancillary Nursing Personnel	10.0		0.23	62.9	0.16	8.4	1.18	9.6	1.04
All Other Personnel	391.4		0.86	424.5	0.92	151.7	2.58	388.6	1.01
Total FTEs	522.	746.0	0.70	728.1	0.72	236.3	2.21	526.5	0.99
FTEs per 100 Patient Census (A					4.04		0.40		
Administrators	75.		6.11	16.3	4.61	21.5	3.49	105.3	0.71
Nurses, Licensed	194.		1.19	168.3	1.16	129.7	1.50	244.2	0.80
Ancillary Nursing Personnel	22.		0.74	48.2	0.46	16.8	1.32	26.2	0.85
All Other Personnel	870.0		2.73	325.5	2.67	301.4	2.89	1,058.7	0.82
Total FTEs	1,161.9	9 524.6	2.21	558.3	2.08	469.3	2.48	1,434.5	0.81
Total Hospital:	Contract with:			icare-certified S				Nursery:	
Beds Set Up & Staffed	18 Health Maintena	Voc		Average Beds Us	sed	0	Bassii		1
Discharges	1 033 Organization (I	1MU) 162	Г	Discharges		0	Total I	Rirthe	168

Discharges 1,033 Inpatient Days 2,789

Organization (HMO) Preferred Provider Organization (PPO)

Discharges Inpatient Days

Yes

0 **Total Births** 168 0 Newborn Days 252

### 070 Mile Bluff Medical Center

Mauston, WI 53948

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	09/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	15	682	2,528	46.2%	6.9	3.7
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	5	0	0	0	0.0%	0.0	0.0
Hospice	4	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	3	156	261	23.8%	0.7	1.7
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	5	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Num	nber	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-	Time	Part-Time	FTE
Administrators/Assistant Administrators	31	5	33.8	Surgical Personnel		4	2	4.6
Physicians & Dentists	22	5	23.8	Radiological Services Personnel	1	5	6	16.4
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		5	3	5.8
Dental Hygienists	0	0	0.0	Occupational Therapists		0	2	1.4
Registered Nurses	64	29	72.7	Occupational Therapy Assistants/Aides		1	2	1.4
Certified Nurse Midwives	1	0	1.0	Physical Therapists		1	2	1.4
Licensed Practical Nurses	4	2	4.9	Physical Therapy Assistants/Aides		2	1	2.2
Ancillary Nursing Personnel	10	1	10.0	Recreational Therapists		3	3	4.0
Physician Assistants	10	6	12.3	Dietitians & Nutritionists		2	0	2.0
Nurse Practitioners	3	1	3.4	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	5	1	5.6	Social Workers		2	2	2.1
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals	5	9	10	62.9
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel	15	2	55	174.8
Pharmacy Personnel	24	2	24.0					
Clinical Laboratory Personnel	10	4	11.5		Total 47	0	148	522.8

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

### 070 Mile Bluff Medical Center

Mauston, WI 53948			All GMS Ho	spitals	Analysis Are	ea	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	6 Value	Ratio	3 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$121,469,036	48.8%	48.2%	1.01	51.9%	0.94	50.4%	0.97	47.4%	1.03
Medical Assistance	\$48,644,303	19.5%	14.2%	1.37	13.6%	1.44	11.9%	1.64	15.6%	1.25
Commercial	\$70,587,062	28.3%	32.4%	0.88	28.8%	0.98	34.9%	0.81	30.3%	0.93
All Other	\$8,397,446	3.4%	5.2%	0.64	5.7%	0.59	2.7%	1.23	6.7%	0.50
Deductions as % of Total Gro										
Medicare	\$85,750,116	34.4%	37.1%	0.93	38.3%	0.90	34.8%	0.99	32.5%	1.06
Medical Assistance	\$19,822,389	8.0%	11.2%	0.71	10.8%	0.74	8.4%	0.94	12.1%	0.66
Commercial	\$13,847,212	5.6%	14.9%	0.37	10.2%	0.55	13.4%	0.42	5.7%	0.97
Charity Care	\$1,541,926	0.6%	0.7%	0.85	0.5%	1.29	0.7%	0.90	1.3%	0.47
Bad Debt	\$1,694,805	0.7%	0.8%	0.80	0.7%	1.02	1.0%	0.71	1.4%	0.49
All Other	\$13,585,047	5.5%	3.1%	1.74	3.7%	1.47	1.9%	2.94	9.6%	0.57
Total Deductions	\$136,241,495	54.7%	67.9%	0.81	64.1%	0.85	60.1%	0.91	62.6%	0.87
Other Revenue & Net Gains of										
Other Revenue as % of Total		6.2%	6.4%	0.97	3.3%	1.89	3.7%	1.69	5.2%	1.20
Net Gains/Losses as % of N	let Income	391.4%	11.1%	35.37	43.0%	9.09	21.8%	18.00	81.6%	4.80
Expenses as % of Total Expe	nses									
Salary/Fringe Benefits	\$52,494,347	42.6%	41.6%	1.02	38.8%	1.10	46.1%	0.92	59.1%	0.72
Supplies & Services	\$64,593,690	52.4%	52.7%	1.00	56.2%	0.93	46.6%	1.12	36.5%	1.44
Capital Component	\$6,154,775	5.0%	5.7%	0.87	4.9%	1.02	7.3%	0.69	4.4%	1.13
Fiscal Statistics										
Operating Margin (%)		-2.4%	6.4%	N/A	1.4%	N/A	8.5%	N/A	-0.6%	3.79
Total Hospital Net Income (	%)	0.8%	7.1%	0.11	2.5%	0.32	10.7%	0.08	-3.6%	N/A
Return on Equity (%)	,	0.9%	3.1%	0.28	0.6%	1.55	2.9%	0.30	-3.3%	N/A
Current Ratio		3.2	2.9	1.11	1.0	3.06	1.7	1.85	4.0	0.79
Days in Net Patient Accoun	ts Receivable	53.1	85.9	0.62	174.2	0.30	136.5	0.39	68.8	0.77
Average Payment Period		72.0	125.5	0.57	378.0	0.19	286.0	0.25	40.0	1.80
Equity Financing (%)		39.1%	57.8%	0.68	34.7%	1.13	49.5%	0.79	39.1%	1.00
Long-Term Debt to Equity R	atio	1.0	0.4	2.63	1.1	0.91	0.6	1.65	1.1	0.95
Times Interest Earned		1.4	12.0	0.12	5.7	0.25	15.7	0.09	-1.6	N/A
Total Asset Turnover		1.0	0.4	2.43	0.2	4.70	0.3	3.94	0.9	1.10
Average Age of Plant (Years	s)	21.0	19.6	1.07	39.8	0.53	26.1	0.81	22.1	0.95
Increase (Decrease) Total N		12.9%	3.9%	3.27	3.0%	4.26	9.7%	1.33	2.9%	4.45
Outpatient Gross Revenue	(% of Total GPR)	81.2%	67.6%	1.20	73.4%	1.11	84.3%	0.96	69.9%	1.16
Net Revenue Statistics	• • • • • • • • • • • • • • • • • • • •									
Inpatient Net Revenue per I	Discharge	\$23,629	\$19,469	1.21	\$16,243	1.45	\$14,823	1.59	\$45,789	0.52
Inpatient Net Revenue per I	Day	\$7,917	\$3,859	2.05	\$3,215	2.46	\$3,524	2.25	\$11,473	0.69
Outpatient Net Revenue pe	r Visit	\$492	\$875	0.56	\$1,234	0.40	\$832	0.59	\$303	1.63
Income Stat	ement		As	ssets		:	Liabili	ities & Fun	d Balances	
Gross Patient Revenue (GPR)	\$249,097,846	Cash & Ca	sh Equivalents		\$22,206,323	Curre	nt Liabilities		\$23	3,668,489
Less Deductions	\$136,241,495		Receivables		\$16,412,319	Long-	Term Debt			6,659,715
Net Patient Revenue	\$112,856,351	Other Rece	eivables		\$729,163		Liabilities			\$0
Plus Other Revenue	\$7,483,144				•		total		\$70	),328,204
Total Revenue	\$120,339,496	Land, Build	lings & Equipmer	nt (Net)	\$34,824,288				•	
Less Expenses	\$123,242,812	Other Asse		` '	\$41,776,967	Unres	stricted Fund Ba	lance	\$45	5,302,425
Non-Operating Gains/Losses	\$3,899,495					Restr	icted Fund Bala	nce	,	\$0
Net Income	\$996,179	Total Asset	S		\$115,949,060		Liabilities & Fun		\$115	5,630,629
	. ,				, , ,					

### 071 Aspirus Medford Hospital & Clinics, Inc

135 S Gibson Street Medford, WI 54451 715-748-8100 Fiscal Year:

Control:

Type: GMS

Critical Access Hospital Other Not-For-Profit

07/01 to 06/30

County: Taylor

Analysis Area: North Central (6)

Volume Group: 3

		All GMS Ho	ospitals	Analysis	Area	Volume G	roup	FY 2023 vs	. 2022
				6		3			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	53.1%	61.5%	0.86	56.9%	0.93	32.8%	1.62	53.2%	1.00
Obstetrics	15.5%	41.1%	0.38	33.7%	0.03	18.9%	0.82	15.9%	0.97
Pediatrics	0.0%	67.0%	N/A	64.1%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	40.0%	61.6%	0.65	51.1%	0.78	35.7%	1.12	42.8%	0.94
Average Census (Patients)									
Adult Medical-Surgical	6.9	24.9	0.28	14.9	0.46	5.6	1.23	6.9	1.00
Obstetrics	1.1	5.0	0.22	3.0	0.36	0.8	1.32	1.1	0.97
Pediatrics	0.0	1.7	N/A	2.6	N/A	0.0	N/A	0.0	N/A
Total Hospital	8.4	44.9	0.19	28.6	0.29	8.1	1.04	9.0	0.94
Average Length of Stay (Days)									
Adult Medical-Surgical	4.3	4.5	0.95	4.7	0.92	3.8	1.13	4.4	0.97
Obstetrics	2.3	2.4	0.96	2.4	0.98	2.1	1.11	2.2	1.06
Pediatrics	0.0	3.8	N/A	4.1	N/A	0.0	N/A	0.0	N/A
Total Hospital	3.8	4.9	0.78	4.1	0.91	3.8	1.00	4.0	0.95
Surgical Operations									
Inpatient	171	989	0.17	1,050	0.16	135	1.27	114	1.50
Outpatient	2,097	4,208	0.50	4,075	0.51	1,616	1.30	1,356	1.55
Inpatient as % of All Surgeries	7.5%	19.0%	0.40	20.5%	0.37	7.7%	0.98	7.8%	0.97
Outpatient Visits									
Non-Emergency Visits	61,330	131,799	0.47	89,194	0.69	55,406	1.11	70,990	0.86
Emergency Visits	11,661	16,822	0.69	12,167	0.96	8,784	1.33	10,785	1.08
Full-Time Equivalents (FTEs)									
Administrators	18.8	17.5	1.08	21.2	0.89	10.8	1.74	20.0	0.94
Nurses, Licensed	51.0	232.9	0.22	219.5	0.23	65.3	0.78	144.6	0.35
Ancillary Nursing Personnel	5.9	42.6	0.14	62.9	0.09	8.4	0.70	33.9	0.17
All Other Personnel	131.6	453.0	0.29	424.5	0.31	151.7	0.87	244.8	0.54
Total FTEs	207.3	746.0	0.28	728.1	0.28	236.3	0.88	443.3	0.47
FTEs per 100 Patient Census (Adjusted)									
Administrators	29.6	12.3	2.41	16.3	1.82	21.5	1.38	31.5	0.94
Nurses, Licensed	80.2	163.8	0.49	168.3	0.48	129.7	0.62	227.8	0.35
Ancillary Nursing Personnel	9.3	30.0	0.31	48.2	0.19	16.8	0.55	53.3	0.17
All Other Personnel	207.1	318.6	0.65	325.5	0.64	301.4	0.69	385.6	0.54
Total FTEs	326.2	524.6	0.62	558.3	0.58	469.3	0.70	698.3	0.47
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	Nursery:	

otal Hospital:

Beds Set Up & Staffed 21

Discharges 810

Inpatient Days 3,068

ntract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

Yes Yes Medicare-certified Swing Beds: Average Beds Used Discharges Inpatient Days

2 Bas 28 Tot 418 Ne

Bassinets 7
Total Births 145
Newborn Days 297

## 071 Aspirus Medford Hospital & Clinics, Inc

Medford, WI 54451

Inpatient Service Area	Level of Service*	Beds Set Up & Staffed 06/30/2023	Discharges & Transfers**	Patient Days of Care	Occupancy Rate (%)	Average Census (Patients)	Average Length of Stay (Days)
General Medical-Surgical					,	,	· •
Adult Medical-Surgical, Acute	1	13	586	2,520	53.1%	6.9	4.3
Orthopedic	3	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	3	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	7	171	396	15.5%	1.1	2.3
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	4	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	3	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	4	0	0	0	0.0%	0.0	0.0
Burn Care	4	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	2	1	53	152	41.6%	0.4	2.9
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	4	0	0	0	0.0%	0.0	0.0
Subacute care	4	0	0	0	0.0%	0.0	0.0
Other inpatient	4	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	18	1	18.8	Surgical Personnel		4	1	4.7
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		9	5	11.5
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		2	5	5.9
Dental Hygienists	0	0	0.0	Occupational Therapists		3	1	3.0
Registered Nurses	21	42	51.0	Occupational Therapy Assistants/Aides		1	1	1.8
Certified Nurse Midwives	0	0	0.0	Physical Therapists		5	3	6.3
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		2	4	4.4
Ancillary Nursing Personnel	3	7	5.9	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		2	0	2.0
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		8	15	16.5
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		39	35	55.0
Pharmacy Personnel	9	7	12.2					
Clinical Laboratory Personnel	3	5	6.4		Total	129	136	207.3

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

### 071 Aspirus Medford Hospital & Clinics, Inc

Medford, WI 54451			All GMS Hos	spitals	Analysis Ar	ea	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	6 Value	Ratio	3 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$82,651,043	45.3%	48.2%	0.94	51.9%	0.87	50.4%	0.90	46.0%	0.99
Medical Assistance	\$27,067,061	14.8%	14.2%	1.05	13.6%	1.09	11.9%	1.24	14.4%	1.03
Commercial	\$61,784,169	33.9%	32.4%	1.05	28.8%	1.18	34.9%	0.97	34.5%	0.98
All Other	\$10,768,241	5.9%	5.2%	1.13	5.7%	1.03	2.7%	2.15	5.1%	1.16
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$53,087,071	29.1%	37.1%	0.79	38.3%	0.76	34.8%	0.84	27.6%	1.06
Medical Assistance	\$19,146,523	10.5%	11.2%	0.94	10.8%	0.97	8.4%	1.25	9.3%	1.13
Commercial	\$17,889,791	9.8%	14.9%	0.66	10.2%	0.97	13.4%	0.74	9.8%	1.00
Charity Care	\$1,801,503	1.0%	0.7%	1.35	0.5%	2.05	0.7%	1.43	1.0%	1.02
Bad Debt	\$1,365,938	0.7%	0.8%	0.88	0.7%	1.12	1.0%	0.78	0.5%	1.65
All Other	\$6,259,447	3.4%	3.1%	1.10	3.7%	0.92	1.9%	1.85	2.6%	1.34
Total Deductions	\$99,550,273	54.6%	67.9%	0.80	64.1%	0.85	60.1%	0.91	50.7%	1.08
Other Revenue & Net Gains o										
Other Revenue as % of Tota	al Revenue	16.9%	6.4%	2.65	3.3%	5.16	3.7%	4.61	10.0%	1.69
Net Gains/Losses as % of N	let Income	5.6%	11.1%	0.50	43.0%	0.13	21.8%	0.26	N/A	N/A
Expenses as % of Total Expenses	nses									
Salary/Fringe Benefits	\$34,288,853	39.8%	41.6%	0.96	38.8%	1.03	46.1%	0.86	46.5%	0.86
Supplies & Services	\$47,791,258	55.5%	52.7%	1.05	56.2%	0.99	46.6%	1.19	48.4%	1.15
Capital Component	\$4,007,062	4.7%	5.7%	0.81	4.9%	0.95	7.3%	0.64	5.2%	0.90
Fiscal Statistics										
Operating Margin (%)		13.6%	6.4%	2.13	1.4%	9.49	8.5%	1.59	14.4%	0.94
Total Hospital Net Income (%	%)	14.2%	7.1%	2.01	2.5%	5.74	10.7%	1.33	5.5%	2.60
Return on Equity (%)		18.6%	3.1%	6.08	0.6%	33.56	2.9%	6.46	2.3%	8.21
Current Ratio		3.8	2.9	1.33	1.0	3.66	1.7	2.22	8.2	0.46
Days in Net Patient Account	s Receivable	57.0	85.9	0.66	174.2	0.33	136.5	0.42	52.4	1.09
Average Payment Period		25.8	125.5	0.21	378.0	0.07	286.0	0.09	45.7	0.57
Equity Financing (%)		74.6%	57.8%	1.29	34.7%	2.15	49.5%	1.51	88.5%	0.84
Long-Term Debt to Equity R	atio	0.2	0.4	0.51	1.1	0.18	0.6	0.32	0.1	3.06
Times Interest Earned		28.1	12.0	2.34	5.7	4.94	15.7	1.80	10.1	2.79
Total Asset Turnover		1.3	0.4	3.03	0.2	5.86	0.3	4.92	0.5	2.83
Average Age of Plant (Years		15.8	19.6	0.81	39.8	0.40	26.1	0.61	13.7	1.16
Increase (Decrease) Total N		-5.5%	3.9%	N/A	3.0%	N/A	9.7%	N/A	6.6%	N/A
Outpatient Gross Revenue (	% of Total GPR)	86.8%	67.6%	1.28	73.4%	1.18	84.3%	1.03	85.9%	1.01
Net Revenue Statistics										
Inpatient Net Revenue per D		\$11,946	\$19,469	0.61	\$16,243	0.74	\$14,823	0.81	\$13,560	0.88
Inpatient Net Revenue per D	=	\$2,868	\$3,859	0.74	\$3,215	0.89	\$3,524	0.81	\$3,109	0.92
Outpatient Net Revenue per	· Visit	\$1,014	\$875	1.16	\$1,234	0.82	\$832	1.22	\$938	1.08
Income State	ement		As	sets			Liabili	ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$182,270,515	Cash & Ca	sh Equivalents		-\$3,665	Curre	nt Liabilities		\$5	5,852,563
Less Deductions	\$99,550,273		Receivables		\$12,915,033	Long-	Term Debt		\$11	1,466,845
Net Patient Revenue	\$82,720,242	Other Rece	eivables		\$169,490		Liabilities			2,177,717
Plus Other Revenue	\$16,872,412	:					total		\$19	9,497,125
Total Revenue	\$99,592,654		lings & Equipmer	nt (Net)	\$53,048,704					
Less Expenses	\$86,087,173	Other Asse	ts		\$10,704,180		tricted Fund Ba		\$57	7,336,618
N O	M704 F40					Doote	cted Fund Bala	200		\$0
Non-Operating Gains/Losses  Net Income	\$794,513 \$14,299,994	Total Asset			\$76,833,742		Liabilities & Fun			6,833,743

### 328 Ascension Wisconsin Hospital - Menomonee Falls

N88W14275 Main Street, Suite 100 Menomonee Falls, WI 53051

262-415-2001

Fiscal Year: Type:

01/01 to 12/31 GMS

County: Analysis Area: Waukesha Southeastern (2A)

General Medical & Surgical

Volume Group: 2

Control: Corporation

		All GMS H	ospitals	Analysis	Area	Volume G	Group	FY 2023	VS.
				2A		2			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	15.8%	61.5%	0.26	63.8%	0.25	19.5%	0.81	0.0%	N/A
Obstetrics	0.0%	41.1%	N/A	44.7%	N/A	12.6%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	15.8%	61.6%	0.26	63.4%	0.25	19.6%	0.81	0.0%	N/A
Average Census (Patients)									
Adult Medical-Surgical	1.3	24.9	0.05	22.9	0.06	2.6	0.49	0.0	N/A
Obstetrics	0.0	5.0	N/A	5.1	N/A	0.5	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	1.3	44.9	0.03	42.7	0.03	2.9	0.44	0.0	N/A
Average Length of Stay (Days)									
Adult Medical-Surgical	1.9	4.5	0.41	4.3	0.43	3.6	0.51	0.0	N/A
Obstetrics	0.0	2.4	N/A	2.3	N/A	1.8	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	1.9	4.9	0.38	4.5	0.42	3.2	0.58	0.0	N/A
Surgical Operations									
Inpatient	0	989	N/A	1,038	N/A	169	N/A	0	N/A
Outpatient	0	4,208	N/A	4,019	N/A	1,744	N/A	0	N/A
Inpatient as % of All Surgeries	0.0%	19.0%	N/A	20.5%	N/A	8.9%	N/A	0.0%	N/A
Outpatient Visits									
Non-Emergency Visits	194	131,799	0.00	117,094	0.00	28,500	0.01	0	N/A
Emergency Visits	10,395	16,822	0.62	18,746	0.55	5,439	1.91	0	N/A
Full-Time Equivalents (FTEs)									
Administrators	0.0	17.5	N/A	14.2	N/A	5.9	N/A	0.0	N/A
Nurses, Licensed	11.7	232.9	0.05	188.0	0.06	39.4	0.30	0.0	N/A
Ancillary Nursing Personnel	0.0	42.6	N/A	37.4	N/A	6.0	N/A	0.0	N/A
All Other Personnel	18.1	453.0	0.04	333.2	0.05	78.1	0.23	0.0	N/A
Total FTEs	29.8	746.0	0.04	572.8	0.05	129.4	0.23	0.0	N/A
FTEs per 100 Patient Census (Adjusted)									
Administrators	0.0	12.3	N/A	10.1	N/A	29.9	N/A	0.0	N/A
Nurses, Licensed	51.5	163.8	0.31	134.3	0.38	199.9	0.26	0.0	N/A
Ancillary Nursing Personnel	0.0	30.0	N/A	26.7	N/A	30.4	N/A	0.0	N/A
All Other Personnel	80.2	318.6	0.25	238.0	0.34	396.6	0.20	0.0	N/A
Total FTEs	131.8	524.6	0.25	409.2	0.32	656.8	0.20	0.0	N/A
Total Hospital:	Contract with:			care-certified S			Newborn	Nursery:	
Beds Set Up & Staffed 8	Health Maintenance	e Yes	Α	verage Beds Us	ed	0	Bassi	inets	0
D: 1			_			•		D: ()	^

Discharges 248 Inpatient Days 462

Organization (HMO) Preferred Provider Organization (PPO)

Yes Yes Discharges 0 Inpatient Days 0

Total Births 0 Newborn Days 0

# **328 Ascension Wisconsin Hospital - Menomonee Falls** Menomonee Falls, WI 53051

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	8	248	462	15.8%	1.3	1.9
Orthopedic	5	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	5	0	0	0	0.0%	0.0	0.0
Hospice	5	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	5	0	0	0	0.0%	0.0	0.0
Obstetrics	5	0	0	0	0.0%	0.0	0.0
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	5	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	0	0	0.0	Surgical Personnel		0	0	0.0
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		5	1	5.0
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		0	0	0.0
Dental Hygienists	0	0	0.0	Occupational Therapists		0	0	0.0
Registered Nurses	11	9	11.7	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		0	0	0.0
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		0	0	0.0
Ancillary Nursing Personnel	0	0	0.0	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		1	4	1.0
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		6	5	6.1
Pharmacy Personnel	0	0	0.0					
Clinical Laboratory Personnel	6	1	6.0		Total	29	20	29.8

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

### 328 Ascension Wisconsin Hospital - Menomonee Falls

Menomonee Falls, WI 53051			All GMS Ho	spitals	Analysis Are	ea	Volume G	roup	FY 2023	3 vs.
Selected Financial Statistics		FY 2023	Value	Ratio	2A Value	Ratio	2 Value	Ratio	FY	Ratio
Gross Revenue as % of Total G	ross Patient Revenue									
Medicare	\$9,726,111	22.7%	48.2%	0.47	53.0%	0.43	47.8%	0.48	0.0%	N/A
Medical Assistance	\$18,913,591	44.2%	14.2%	3.11	11.4%	3.89	12.9%	3.44	0.0%	N/A
Commercial	\$8,252,749	19.3%	32.4%	0.60	32.8%	0.59	35.2%	0.55	0.0%	N/A
All Other	\$5,872,389	13.7%	5.2%	2.63	2.8%	4.92	4.2%	3.27	0.0%	N/A
Deductions as % of Total Gross	Patient Revenue									
Medicare	\$0	0.0%	37.1%	N/A	43.5%	N/A	28.9%	N/A	0.0%	N/A
Medical Assistance	\$0	0.0%	11.2%	N/A	9.4%	N/A	8.0%	N/A	0.0%	N/A
Commercial	\$0	0.0%	14.9%	N/A	15.9%	N/A	13.7%	N/A	0.0%	N/A
Charity Care	\$40,719	0.1%	0.7%	0.13	0.8%	0.12	0.6%	0.17	0.0%	N/A
Bad Debt	\$19,030	0.0%	0.8%	0.05	0.9%	0.05	0.8%	0.05	0.0%	N/A
All Other	\$34,493,464	80.7%	3.1%	25.76	1.8%	46.00	5.2%	15.44	0.0%	N/A
Total Deductions	\$34,553,213	80.8%	67.9%	1.19	72.2%	1.12	57.3%	1.41	0.0%	N/A
Other Revenue & Net Gains or I	Losses									
Other Revenue as % of Total F	Revenue	0.0%	6.4%	0.00	4.3%	0.00	2.9%	0.00	0.0%	N/A
Net Gains/Losses as % of Net	Income	7.6%	11.1%	0.69	N/A	N/A	7.9%	0.97	0.0%	N/A
Expenses as % of Total Expens	es									
Salary/Fringe Benefits	\$3,474,138	36.9%	41.6%	0.89	38.8%	0.95	41.9%	0.88	0.0%	N/A
Supplies & Services	\$4,205,360	44.7%	52.7%	0.85	53.3%	0.84	51.7%	0.86	0.0%	N/A
Capital Component	\$1,735,549	18.4%	5.7%	3.21	7.9%	2.33	6.4%	2.87	0.0%	N/A
Fiscal Statistics										
Operating Margin (%)		-14.7%	6.4%	N/A	9.2%	N/A	12.9%	N/A	0.0%	N/A
Total Hospital Net Income (%)		-16.1%	7.1%	N/A	8.1%	N/A	13.9%	N/A	0.0%	N/A
Return on Equity (%)		-8.5%	3.1%	N/A	4.9%	N/A	1.2%	N/A	0.0%	N/A
Current Ratio		1.4	2.9	0.49	12.4	0.11	1.0	1.42	0.0	N/A
Days in Net Patient Accounts I	Receivable	60.1	85.9	0.70	50.4	1.19	442.3	0.14	0.0	N/A
Average Payment Period		64.7	125.5	0.52	31.3	2.07	1183.6	0.05	0.0	N/A
Equity Financing (%)		0.0%	57.8%	N/A	85.9%	N/A	33.2%	N/A	0.0%	N/A
Long-Term Debt to Equity Rati	io	0.0	0.4	N/A	0.1	N/A	1.2	N/A	0.0	N/A
Times Interest Earned		0.0	12.0	N/A	8.8	N/A	46.5	N/A	0.0	N/A
Total Asset Turnover		0.5	0.4	1.25	0.6	0.87	0.1	6.38	0.0	N/A
Average Age of Plant (Years)		2.2	19.6	0.11	11.9	0.18	99.6	0.02	0.0	N/A
Increase (Decrease) Total Net	Patient Revenue	18.4%	3.9%	4.66	0.8%	22.01	20.1%	0.91	0.0%	N/A
Outpatient Gross Revenue (%		94.4%	67.6%	1.40	68.7%	1.37	85.5%	1.10	N/A	N/A
Net Revenue Statistics										
Inpatient Net Revenue per Dis	scharge	\$4,757	\$19,469	0.24	\$14,690	0.32	\$16,973	0.28	\$0	N/A
Inpatient Net Revenue per Da		\$2,570	\$3,859	0.67	\$3,206	0.80	\$3,576	0.72	\$0	N/A
Outpatient Net Revenue per V		\$666	\$875	0.76	\$746	0.89	\$948	0.70	\$0	N/A
Income Staten				sets	•	1	•	ties & Fund		-
Gross Patient Revenue (GPR)	\$42,764,840	Cash & Ca	sh Equivalents	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	\$1,000	Curre	ent Liabilities	tioo a r aire		,660,323
Less Deductions	\$34,553,213		Receivables		\$1,352,915		-Term Debt		Ψ.	\$0
Net Patient Revenue	\$8,211,627	Other Rece			\$7,033	, .	Liabilities		\$10	9,924,629
Plus Other Revenue	\$64		5.145100		Ψ1,000		ototal			,584,952
Total Revenue	\$8,211,691	Land Build	lings & Equipmer	nt (Net)	\$288,484	Cur	, co.co.i		ا علا	,004,002
Less Expenses	\$9,415,047	Other Asse		(1101)	\$13,739,729	: Unred	stricted Fund Ba	lance	_\$2	3,195,791
Non-Operating Gains/Losses	-\$99,276	: Culci Asse			ψ10,100,120		icted Fund Bala		-φυ	5, 195,791 \$0
Net Income	-\$1,302,632	Total Asset	e		\$15,389,161		Liabilities & Fur		¢15	ىق 3,389,161
14Ct IIIOOIIIC	-ψ1,302,032	I I I I I I I I I I I I I I I I I I I	J		ψ10,000,101	iolai	LIGDIIIIIGS & I'UI	u Dalaille	φιο	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

### 072 Froedtert Menomonee Falls Hospital

W180 N8085 Town Hall Road Menomonee Falls, WI 53051

Organization (PPO)

262-251-1000

Fiscal Year: Type:

07/01 to 06/30

GMS

General Medical & Surgical

County: Analysis Area: Waukesha Southeastern (2A)

Volume Group:

Control:	Other Not-For-Profit
COLLIGO.	Other Note of Front

			All GMS Ho	ospitals	Analysis <i>i</i> 2A	Area	Volume G 6	roup	FY 2023	3 vs. 2022
Selected Utilization Statistics		FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	. Ratio
Occupancy Rate (%)										
Adult Medical-Surgical		70.3%	61.5%	1.14	63.8%	1.10	62.5%	1.13	56.1%	1.25
Obstetrics		27.5%	41.1%	0.67	44.7%	0.11	35.5%	0.77	27.3%	1.01
Pediatrics		0.0%	67.0%	N/A	0.0%	N/A	90.3%	N/A	0.0%	N/A
Total Hospital		63.6%	61.6%	1.03	63.4%	1.00	61.3%	1.04	54.3%	1.17
Average Census (Patients)										
Adult Medical-Surgical		53.4	24.9	2.14	22.9	2.33	27.9	1.91	59.4	
Obstetrics		4.9	5.0	0.99	5.1	0.97	4.2	1.18	4.9	
Pediatrics		0.0	1.7	N/A	0.0	N/A	3.6	N/A	0.0	
Total Hospital		99.3	44.9	2.21	42.7	2.33	54.3	1.83	109.7	0.90
Average Length of Stay (Day	ys)									
Adult Medical-Surgical		4.3	4.5	0.95	4.3	1.00	4.4	0.97	4.3	
Obstetrics		2.3	2.4	0.96	2.3	1.00	2.4	0.97	2.3	1.02
Pediatrics		0.0	3.8	N/A	0.0	N/A	3.4	N/A	0.0	N/A
Total Hospital		4.3	4.9	0.89	4.5	0.97	4.7	0.92	4.4	0.98
Surgical Operations										
Inpatient		2,566	989	2.59	1,038	2.47	1,120	2.29	2,494	
Outpatient		5,989	4,208	1.42	4,019	1.49	5,321	1.13	5,731	1.05
Inpatient as % of All Surge	ries	30.0%	19.0%	1.58	20.5%	1.46	17.4%	1.72	30.3%	0.99
Outpatient Visits										
Non-Emergency Visits		76,001	131,799	0.58	117,094	0.65	201,183	0.38	74,850	
Emergency Visits		21,301	16,822	1.27	18,746	1.14	23,507	0.91	20,867	1.02
Full-Time Equivalents (FTEs	s)									
Administrators		69.6	17.5	3.98	14.2	4.91	18.1	3.84	77.6	
Nurses, Licensed		297.1	232.9	1.28	188.0	1.58	312.2	0.95	307.8	
Ancillary Nursing Personne	el	52.7	42.6	1.24	37.4	1.41	44.9	1.17	59.2	
All Other Personnel		585.4	453.0	1.29	333.2	1.76	592.5	0.99	587.7	
Total FTEs		1,004.8	746.0	1.35	572.8	1.75	967.7	1.04	1,032.3	0.97
FTEs per 100 Patient Censu	s (Adjusted)									
Administrators		29.7	12.3	2.42	10.1	2.94	9.7	3.05	33.1	
Nurses, Licensed		126.9	163.8	0.77	134.3	0.94	167.7	0.76	131.4	
Ancillary Nursing Personne	el	22.5	30.0	0.75	26.7	0.84	24.1	0.93	25.3	
All Other Personnel		250.0	318.6	0.78	238.0	1.05	318.3	0.79	250.8	
Total FTEs		429.1	524.6	0.82	409.2	1.05	519.9	0.83	440.6	0.97
Total Hospital:		Contract with:			care-certified Sv				Nursery:	
Beds Set Up & Staffed	156	Health Maintenance	Voo		verage Beds Use	ed	0	Bassir		18
Discharges	8,384	Organization (HMO)	Yes		ischarges		0	Total F		733
Inpatient Days	36,235	Preferred Provider	V	Ir	patient Days		0	Newb	orn Days	1,357

Yes

# **072 Froedtert Menomonee Falls Hospital** Menomonee Falls, WI 53051

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	76	4,516	19,508	70.3%	53.4	4.3
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	3	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	2	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	18	777	1,804	27.5%	4.9	2.3
Psychiatric	1	0	666	3,417	0.0%	9.4	5.1
Alcoholism/chemical dependency	2	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	15	472	3,311	60.5%	9.1	7.0
Step-Down (Special Care)	1	39	1,916	7,898	55.5%	21.6	4.1
Neonatal Intensive/Intermediate Care	1	8	37	297	10.2%	8.0	8.0
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	69	1	69.6	Surgical Personnel	17	14	24.5
Physicians & Dentists	0	0	0.0	Radiological Services Personnel	22	50	53.9
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	11	5	12.9
Dental Hygienists	0	0	0.0	Occupational Therapists	2	18	11.6
Registered Nurses	167	199	289.3	Occupational Therapy Assistants/Aides	0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists	7	23	20.0
Licensed Practical Nurses	1	3	2.5	Physical Therapy Assistants/Aides	0	3	8.0
Ancillary Nursing Personnel	15	66	52.7	Recreational Therapists	0	1	0.5
Physician Assistants	0	0	0.0	Dietitians & Nutritionists	3	4	6.1
Nurse Practitioners	2	1	2.1	Psychologists	0	0	0.0
Certified Registered Nurse Anesthetists	0	3	1.2	Social Workers	11	9	14.9
Clinical Nurse Specialists	2	0	2.0	All Other Health Professionals	91	125	156.6
Health Info Mgmt-Administrators/Technicians	2	0	2.0	All Other Personnel	114	126	182.3
Pharmacy Personnel	49	36	63.9				
Clinical Laboratory Personnel	19	6	23.7		Total 610	706	1,004.8

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

### 072 Froedtert Menomonee Falls Hospital

Menomonee Falls, WI 53051			All GMS Hos	spitals	Analysis Are	а	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	2A Value	Ratio	6 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$518,890,712	58.2%	48.2%	1.21	53.0%	1.10	44.9%	1.30	57.0%	1.02
Medical Assistance	\$87,230,956	9.8%	14.2%	0.69	11.4%	0.86	18.0%	0.54	10.1%	0.97
Commercial	\$269,178,622	30.2%	32.4%	0.93	32.8%	0.92	32.5%	0.93	31.0%	0.97
All Other	\$15,933,455	1.8%	5.2%	0.34	2.8%	0.64	4.6%	0.39	1.8%	0.97
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$418,093,021	46.9%	37.1%	1.27	43.5%	1.08	35.8%	1.31	45.5%	1.03
Medical Assistance	\$71,930,418	8.1%	11.2%	0.72	9.4%	0.86	14.0%	0.58	8.3%	0.98
Commercial	\$133,113,994	14.9%	14.9%	1.00	15.9%	0.94	13.9%	1.08	14.8%	1.01
Charity Care	\$2,107,411	0.2%	0.7%	0.32	0.8%	0.29	0.5%	0.44	0.3%	0.78
Bad Debt	\$10,106,271	1.1%	0.8%	1.34	0.9%	1.27	0.8%	1.37	0.6%	1.78
All Other	\$10,564,840	1.2%	3.1%	0.38	1.8%	0.68	2.9%	0.41	1.2%	0.98
Total Deductions	\$645,915,955	72.5%	67.9%	1.07	72.2%	1.00	67.9%	1.07	70.6%	1.03
Other Revenue & Net Gains o										
Other Revenue as % of Total		3.9%	6.4%	0.60	4.3%	0.90	6.1%	0.64	4.4%	0.89
Net Gains/Losses as % of N		119.2%	11.1%	10.77	N/A	N/A	10.0%	11.94	195.9%	0.61
Expenses as % of Total Expen										
Salary/Fringe Benefits	\$117,145,495	46.8%	41.6%	1.13	38.8%	1.21	43.9%	1.07	49.3%	0.95
Supplies & Services	\$120,651,495	48.2%	52.7%	0.92	53.3%	0.90	49.1%	0.98	45.4%	1.06
Capital Component	\$12,393,702	5.0%	5.7%	0.86	7.9%	0.63	6.9%	0.72	5.3%	0.93
Fiscal Statistics										
Operating Margin (%)		2.0%	6.4%	0.31	9.2%	0.21	7.1%	0.28	5.1%	0.38
Total Hospital Net Income (%	%)	-11.6%	7.1%	N/A	8.1%	N/A	7.8%	N/A	-6.0%	1.95
Return on Equity (%)	-,	-21.6%	3.1%	N/A	4.9%	N/A	2.1%	N/A	-11.0%	1.96
Current Ratio		2.8	2.9	0.97	12.4	0.22	2.2	1.26	2.2	1.26
Days in Net Patient Account	s Receivable	40.1	85.9	0.47	50.4	0.80	119.9	0.33	46.2	0.87
Average Payment Period		15.4	125.5	0.12	31.3	0.49	229.7	0.07	27.0	0.57
Equity Financing (%)		90.5%	57.8%	1.57	85.9%	1.05	53.3%	1.70	79.0%	1.14
Long-Term Debt to Equity R	atio	0.0	0.4	0.01	0.1	0.08	0.5	0.01	0.0	N/A
Times Interest Earned		-13.2	12.0	N/A	8.8	N/A	9.1	N/A	-6.0	2.20
Total Asset Turnover		2.1	0.4	4.94	0.6	3.46	0.3	7.93	2.1	1.03
Average Age of Plant (Years	3)	19.6	19.6	1.00	11.9	1.64	25.3	0.78	17.9	1.10
Increase (Decrease) Total N		-1.3%	3.9%	N/A	0.8%	N/A	4.1%	N/A	5.6%	N/A
Outpatient Gross Revenue (		56.7%	67.6%	0.84	68.7%	0.83	71.5%	0.79	53.1%	1.07
Net Revenue Statistics										
Inpatient Net Revenue per D	Discharge	\$14,493	\$19,469	0.74	\$14,690	0.99	\$18,306	0.79	\$14.089	1.03
Inpatient Net Revenue per D		\$3,286	\$3,859	0.85	\$3,206	1.03	\$3,976	0.83	\$3,188	1.03
Outpatient Net Revenue per		\$1,376	\$875	1.57	\$746	1.84	\$752	1.83	\$1,316	1.05
Income State		;		sets	**	1			d Balances	
Gross Patient Revenue (GPR)	\$891,233,745	Cash & Ca	sh Equivalents	3613	\$11,315	Curre	nt Liabilities	ties & i uii		),175,579
Less Deductions	\$645,915,955		Receivables		\$26,939,101		Term Debt			\$533,788
Net Patient Revenue	\$245,317,790	Other Rece			\$180,316		Liabilities			\$805,633
Plus Other Revenue	\$9,882,304	Culei Nece	PINADICS		ψ100,310		ototal			1,515,000
Total Revenue	\$255,200,092	Land Ruile	lings & Equipmer	nt (Net)	\$82,966,776	Jul	notal .		ФП	1,515,000
Less Expenses	\$250,190,692	Other Asse	•	it (1 <b>1</b> 0t)	\$10,702,492	Horos	stricted Fund Ba	lance	¢100	9,285,000
Non-Operating Gains/Losses	-\$31,043,400	Cuici Asse	10		ψ10,102,432		icted Fund Bala			\$790,000
Net Income		Total Asset	c		\$120,800,000		Liabilities & Fun			
NET HICOINE	-\$26,034,000	Total Asset	5		φ120,000,000	Total	LIADIIIIIUUUS & FUN	u balance	\$12U	0,800,000

### 073 Mayo Clinic Health System - Red Cedar in Menomonie

2321 Stout Road Menomonie, WI 54751

715-235-5531

Fiscal Year: Type:

Control:

01/01 to 12/31

GMS Critical Access Hospital Other Not-For-Profit County: Analysis Area: Dunn

Area: West Central (5A)

Volume Group: 5

		All GMS Ho	ospitals	Analysis	Area	Volume G	roup	FY 2023 vs	. 2022
				5A		5			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	38.8%	61.5%	0.63	56.8%	0.68	54.8%	0.71	50.7%	0.76
Obstetrics	0.0%	41.1%	N/A	34.7%	N/A	34.5%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	42.8%	61.6%	0.69	54.3%	0.79	59.6%	0.72	52.8%	0.81
Average Census (Patients)									
Adult Medical-Surgical	6.2	24.9	0.25	12.6	0.49	15.8	0.39	7.1	0.87
Obstetrics	0.0	5.0	N/A	2.6	N/A	2.9	N/A	1.3	0.00
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	8.6	44.9	0.19	18.5	0.46	29.6	0.29	9.5	0.90
Average Length of Stay (Days)									
Adult Medical-Surgical	3.4	4.5	0.75	4.3	0.79	4.2	0.82	3.2	1.06
Obstetrics	0.0	2.4	N/A	2.3	N/A	2.3	N/A	2.1	0.00
Pediatrics	0.0	3.8	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	3.5	4.9	0.73	4.4	0.80	4.4	0.81	3.2	1.12
Surgical Operations									
Inpatient	17	989	0.02	358	0.05	409	0.04	47	0.36
Outpatient	2,142	4,208	0.51	2,715	0.79	2,735	0.78	2,175	0.98
Inpatient as % of All Surgeries	0.8%	19.0%	0.04	11.6%	0.07	13.0%	0.06	2.1%	0.37
Outpatient Visits									
Non-Emergency Visits	119,717	131,799	0.91	80,185	1.49	92,528	1.29	113,892	1.05
Emergency Visits	14,249	16,822	0.85	8,854	1.61	17,976	0.79	13,631	1.05
Full-Time Equivalents (FTEs)									
Administrators	1.0	17.5	0.06	10.4	0.10	12.7	0.08	1.0	1.00
Nurses, Licensed	126.5	232.9	0.54	132.4	0.96	137.2	0.92	131.3	0.96
Ancillary Nursing Personnel	18.6	42.6	0.44	20.9	0.89	29.9	0.62	16.8	1.11
All Other Personnel	288.1	453.0	0.64	273.9	1.05	239.1	1.20	171.6	1.68
Total FTEs	434.2	746.0	0.58	437.6	0.99	418.9	1.04	320.8	1.35
FTEs per 100 Patient Census (Adjusted)									
Administrators	1.1	12.3	0.09	13.2	80.0	10.9	0.10	1.1	0.94
Nurses, Licensed	135.0	163.8	0.82	167.9	0.80	117.7	1.15	149.2	0.90
Ancillary Nursing Personnel	19.9	30.0	0.66	26.5	0.75	25.6	0.78	19.1	1.04
All Other Personnel	307.5	318.6	0.97	347.5	0.88	205.0	1.50	194.9	1.58
Total FTEs	463.4	524.6	0.88	555.1	0.83	359.2	1.29	364.4	1.27
Total Hospital:	Contract with:		Ma al:	care cortified S	ulaa Dada.		Marrilaama	Nurcong	

Total Hospital:

Beds Set Up & Staffed 20
Discharges 883
Inpatient Days 3,125

Contract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

Yes Yes Medicare-certified Swing Beds:
Average Beds Used
Discharges
Inpatient Days

5 184 1,917

Newborn Nursery:

Bassinets 0

Total Births 0

Newborn Days 0

# **073 Mayo Clinic Health System - Red Cedar in Menomonie** Menomonie, WI 54751

,	l aval af	Beds Set Up & Staffed	D:b 0	Dation t Davis	0	Average Census	Average Length of Stay
Inpatient Service Area	Level of Service*	12/31/2023	Discharges & Transfers**	Patient Days of Care	Occupancy Rate (%)	(Patients)	(Days)
General Medical-Surgical					,	,	( , , ,
Adult Medical-Surgical, Acute	1	16	662	2,263	38.8%	6.2	3.4
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	3	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	1	4	221	862	59.0%	2.4	3.9
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	2	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	1	0	1.0	Surgical Personnel		0	9	5.9
Physicians & Dentists	29	15	35.4	Radiological Services Personnel		10	21	19.7
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		2	13	7.1
Dental Hygienists	0	0	0.0	Occupational Therapists		3	1	3.1
Registered Nurses	27	108	90.4	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		7	6	11.4
Licensed Practical Nurses	7	22	22.4	Physical Therapy Assistants/Aides		1	5	4.2
Ancillary Nursing Personnel	3	28	18.6	Recreational Therapists		0	0	0.0
Physician Assistants	6	7	10.2	Dietitians & Nutritionists		0	4	1.7
Nurse Practitioners	7	11	11.7	Psychologists		0	1	8.0
Certified Registered Nurse Anesthetists	1	2	2.0	Social Workers		3	3	4.5
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		46	23	59.8
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		66	17	78.1
Pharmacy Personnel	6	20	11.4					
Clinical Laboratory Personnel	16	3	17.7		Total	247	338	434.2

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

### 073 Mayo Clinic Health System - Red Cedar in Menomonie

Menomonie, WI 54751			All GMS Ho	ospitals	Analysis A	Area	Volume (	Group	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	5A Value	Ratio	5 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$148,541,475	52.6%	48.2%	1.09	51.7%	1.02	51.3%	1.02	50.1%	1.05
Medical Assistance	\$33,908,842	12.0%	14.2%	0.85	12.2%	0.99	15.3%	0.78	13.1%	0.92
Commercial	\$89,563,257	31.7%	32.4%	0.98	31.5%	1.01	29.5%	1.07	33.6%	0.95
All Other	\$10,287,287	3.6%	5.2%	0.70	4.7%	0.78	3.8%	0.96	3.3%	1.11
Deductions as % of Total Gros	ss Patient Revenue									
Medicare	\$96,785,533	34.3%	37.1%	0.92	34.8%	0.98	39.7%	0.86	31.8%	1.08
Medical Assistance	\$23,700,119	8.4%	11.2%	0.75	8.8%	0.95	12.1%	0.69	9.0%	0.93
Commercial	\$22,088,512	7.8%	14.9%	0.52	10.5%	0.75	13.1%	0.60	8.4%	0.93
Charity Care	\$2,019,921	0.7%	0.7%	0.98	0.4%	1.90	0.8%	0.88	0.8%	0.92
Bad Debt	\$5,206,848	1.8%	0.8%	2.18	1.1%	1.62	1.2%	1.55	1.3%	1.45
All Other	\$4,987,366	1.8%	3.1%	0.56	3.0%	0.58	2.2%	0.79	1.5%	1.19
Total Deductions	\$154,788,299	54.8%	67.9%	0.81	58.7%	0.93	69.2%	0.79	52.7%	1.04
Other Revenue & Net Gains of										
Other Revenue as % of Tota		3.9%	6.4%	0.60	4.2%	0.92	3.8%	1.01	3.4%	1.12
Net Gains/Losses as % of N		1.8%	11.1%	0.16	33.8%	0.05	15.2%	0.12	N/A	N/A
Expenses as % of Total Exper										
Salary/Fringe Benefits	\$50,885,721	50.0%	41.6%	1.20	48.8%	1.02	40.1%	1.25	49.5%	1.01
Supplies & Services	\$47,599,868;	46.7%	52.7%	0.89	46.5%	1.00	54.4%	0.86	47.1%	0.99
Capital Component	\$3,337,025	3.3%	5.7%	0.57	4.7%	0.70	5.5%	0.60	3.4%	0.97
Fiscal Statistics										
Operating Margin (%)		23.2%	6.4%	3.65	4.9%	4.76	5.0%	4.67	19.4%	1.20
Total Hospital Net Income (%	6)	23.5%	7.1%	3.32	7.2%	3.28	5.8%	4.05	19.0%	1.24
Return on Equity (%)	-,	31.0%	3.1%	10.14	1.3%	23.76	2.3%	13.40	26.9%	1.15
Current Ratio		83.3	2.9	29.00	1.1	73.96	2.8	29.76	13.6	6.12
Days in Net Patient Accounts	s Receivable	42.7	85.9	0.50	210.1	0.20	86.5	0.49	50.3	0.85
Average Payment Period		3.0	125.5	0.02	460.7	0.01	128.9	0.02	14.8	0.20
Equity Financing (%)		80.2%	57.8%	1.39	38.6%	2.08	62.5%	1.28	82.0%	0.98
Long-Term Debt to Equity Ra	atio	0.0	0.4	N/A	0.9	N/A	0.3	N/A	0.0	N/A
Times Interest Earned		16,083.7	12.0	1,336.6	22.9	700.85	12.9	1,243.8	1,815.9	8.86
Total Asset Turnover		1.3	0.4	3.07	0.2	7.40	0.4	3.33	1.4	0.92
Average Age of Plant (Years	)	15.5	19.6	0.79	56.0	0.28	21.5	0.72	14.8	1.05
Increase (Decrease) Total N		3.3%	3.9%	0.84	7.4%	0.45	0.2%	17.34	-2.3%	N/A
Outpatient Gross Revenue (		90.8%	67.6%	1.34	76.6%	1.19	74.2%	1.22	89.2%	1.02
Net Revenue Statistics	20 30. 19 <del>30</del> . 30. 137								<del></del>	
Inpatient Net Revenue per D	)ischarge	\$18,163	\$19,469	0.93	\$17,024	1.07	\$12,524	1.45	\$16,119	1.13
Inpatient Net Revenue per D		\$3,609	\$3,859	0.94	\$3,633	0.99	\$2,770	1.30	\$3,566	1.01
Outpatient Net Revenue per		\$844	\$875	0.96	\$979	0.86	\$766	1.10	\$833	1.01
		; <del>\\ \\ \\ \\ \\ \\ \\ \\ \\ \\ \\ \\ \\</del>	1		ΨΟΙΟ	:	•			1.01
Income State	\$282,300,861	Cach & Ca	sh Equivalents	ssets	¢2.22	Q Curro	ent Liabilities	lities & Fun		¢202 632
Gross Patient Revenue (GPR)			t Receivables		\$2,22					\$802,638
Less Deductions	\$154,788,299 \$127,512,562	Other Rece			\$14,905,30 \$361,03	, .	Term Debt		<b>#4</b>	\$0 190 629
Net Patient Revenue Plus Other Revenue	\$127,512,562 \$5,107,163	Other Rece	ervables		\$361,92		Liabilities			9,189,628
Total Revenue	\$5,107,163 \$132,610,725	Land Duile	lings & Equipms	opt (Not)	¢25.054.44		ototal		\$18	9,992,266
	\$132,619,725		lings & Equipme	iii (ivet)	\$25,051,41		atriotod Fund D	alanas	<b>ው</b> በ	1 105 104
Less Expenses	\$101,822,614	Other Asse	:15		\$60,796,80		stricted Fund B			1,125,404
Non-Operating Gains/Losses	\$564,064 \$21,261,175	Total Asset	•		¢101 117 07		icted Fund Bal			2,722,490
Net Income	\$31,361,175	Total Asset	S		\$101,117,67	u ; lotal	Liabilities & Fu	ind Balance	\$10	1,117,670

### 110 Ascension Columbia St. Mary's Hospital Ozaukee

13111 N Port Washington Rd

Mequon, WI 53097

262-243-7300

Fiscal Year: 07/01 to 06/30

Type: GMS

Control:

General Medical & Surgical Religious Organization

County: Analysis Area:

Ozaukee Southeastern (2A)

/olume	Group:	5

		All GMS Hospitals		Analysis Area 2A		Volume Group 5		FY 2023 \	/s. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	78.6%	61.5%	1.28	63.8%	1.23	54.8%	1.44	94.0%	0.84
Obstetrics	36.5%	41.1%	0.89	44.7%	0.05	34.5%	1.06	46.9%	0.78
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	74.2%	61.6%	1.20	63.4%	1.17	59.6%	1.25	77.4%	0.96
Average Census (Patients)									
Adult Medical-Surgical	25.2	24.9	1.01	22.9	1.10	15.8	1.59	30.1	0.84
Obstetrics	2.2	5.0	0.44	5.1	0.43	2.9	0.75	2.8	0.78
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	54.9	44.9	1.22	42.7	1.29	29.6	1.85	58.8	0.93
Average Length of Stay (Days)									
Adult Medical-Surgical	5.4	4.5	1.19	4.3	1.25	4.2	1.30	4.9	1.10
Obstetrics	2.3	2.4	0.96	2.3	1.00	2.3	1.01	2.4	0.99
Pediatrics	0.0	3.8	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	5.2	4.9	1.08	4.5	1.17	4.4	1.20	5.2	1.02
Surgical Operations									
Inpatient	684	989	0.69	1,038	0.66	409	1.67	817	0.84
Outpatient	4,009	4,208	0.95	4,019	1.00	2,735	1.47	3,925	1.02
Inpatient as % of All Surgeries	14.6%	19.0%	0.77	20.5%	0.71	13.0%	1.12	17.2%	0.85
Outpatient Visits									
Non-Emergency Visits	201,261	131,799	1.53	117,094	1.72	92,528	2.18	236,979	0.85
Emergency Visits	13,624	16,822	0.81	18,746	0.73	17,976	0.76	14,703	0.93
Full-Time Equivalents (FTEs)									
Administrators	10.6	17.5	0.61	14.2	0.75	12.7	0.84	11.6	0.91
Nurses, Licensed	148.3	232.9	0.64	188.0	0.79	137.2	1.08	151.7	0.98
Ancillary Nursing Personnel	29.0	42.6	0.68	37.4	0.78	29.9	0.97	3.7	7.76
All Other Personnel	262.4	453.0	0.58	333.2	0.79	239.1	1.10	281.2	0.93
Total FTEs	450.4	746.0	0.60	572.8	0.79	418.9	1.08	448.2	1.00
FTEs per 100 Patient Census (Adjusted)									
Administrators	6.0	12.3	0.49	10.1	0.59	10.9	0.55	7.0	0.86
Nurses, Licensed	83.8	163.8	0.51	134.3	0.62	117.7	0.71	91.0	0.92
Ancillary Nursing Personnel	16.4	30.0	0.55	26.7	0.61	25.6	0.64	2.2	7.31
All Other Personnel	148.3	318.6	0.47	238.0	0.62	205.0	0.72	168.7	0.88
Total FTEs	254.5	524.6	0.49	409.2	0.62	359.2	0.71	268.9	0.95
Total Hospital:	Contract with:			care-certified S				Nursery:	
Beds Set Up & Staffed 74	Health Maintenance	e Vec	Α	verage Beds Us	ed	0	Bassi	nets	3

Beds Set Up & Staffed 74 Discharges 3,821 Inpatient Days 20,046

Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

Yes Yes Average Beds Used Discharges Inpatient Days

0 Bassinets 0 **Total Births** 320 0 Newborn Days 606

## 110 Ascension Columbia St. Mary's Hospital Ozaukee

Mequon, WI 53097

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	32	1,700	9,183	78.6%	25.2	5.4
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	3	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	4	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	6	342	799	36.5%	2.2	2.3
Psychiatric	1	12	657	3,171	72.4%	8.7	4.8
Alcoholism/chemical dependency	2	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	3	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	24	1,122	6,893	78.7%	18.9	6.1
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0_	0_	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	10	2	10.6	Surgical Personnel		19	13	24.1
Physicians & Dentists	19	8	24.2	Radiological Services Personnel		23	19	33.2
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		8	8	8.5
Dental Hygienists	0	0	0.0	Occupational Therapists		3	9	4.9
Registered Nurses	100	99	139.2	Occupational Therapy Assistants/Aides		1	1	1.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		3	7	3.0
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		1	2	1.0
Ancillary Nursing Personnel	21	34	29.0	Recreational Therapists		0	0	0.0
Physician Assistants	1	1	1.5	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	6	8	9.2	Psychologists		0	1	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		5	5	7.5
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		39	16	41.4
Health Info Mgmt-Administrators/Technicians	2	0	2.0	All Other Personnel		41	16	48.6
Pharmacy Personnel	16	4	18.5					
Clinical Laboratory Personnel	0	0	0.0		Total	357	259	450.4

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

110 Ascension	Columbia St	. Mary's Hospita	l Ozaukee
---------------	-------------	------------------	-----------

\$1,794,167

Net Income

**Total Assets** 

Mequon, WI 53097			All GMS Hos	spitals	Analysis Are	a	Volume G	roup	FY 2023 vs	. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	2A Value	Ratio	5 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$290,303,884	57.2%	48.2%	1.19	53.0%	1.08	51.3%	1.11	58.4%	0.98
Medical Assistance	\$42,404,761	8.4%	14.2%	0.59	11.4%	0.74	15.3%	0.55	7.1%	1.1
Commercial	\$167,840,633	33.1%	32.4%	1.02	32.8%	1.01	29.5%	1.12	32.8%	1.0
All Other	\$6,602,230	1.3%	5.2%	0.25	2.8%	0.47	3.8%	0.34	1.7%	0.7
Deductions as % of Total Gro										
Medicare	\$240,769,953	47.5%	37.1%	1.28	43.5%	1.09	39.7%	1.20	47.7%	1.0
Medical Assistance	\$37,573,796	7.4%	11.2%	0.66	9.4%	0.79	12.1%	0.61	6.1%	1.2
Commercial	\$92,248,727	18.2%	14.9%	1.22	15.9%	1.15	13.1%	1.39	17.7%	1.0
Charity Care	\$2,476,367	0.5%	0.7%	0.67	0.8%	0.59	0.8%	0.60	0.6%	0.8
Bad Debt	\$3,905,205	0.8%	0.8%	0.91	0.9%	0.86	1.2%	0.65	1.0%	0.7
All Other	\$4,211,720	0.8%	3.1%	0.27	1.8%	0.47	2.2%	0.37	0.9%	0.9
Total Deductions	\$381,185,768	75.2%	67.9%	1.11	72.2%	1.04	69.2%	1.09	74.1%	1.0
Other Revenue & Net Gains o		: : : : : : : : : : : : : : :				! !	<del></del>	! ! ! • •		! !
Other Revenue as % of Total		0.7%	6.4%	0.11	4.3%	0.17	3.8%	0.19	0.8%	0.9
Net Gains/Losses as % of N		N/A	11.1%	N/A	N/A	N/A	15.2%	N/A	24.9%	N/
Expenses as % of Total Expenses						! ?//	<del></del>	<del></del>	<del> </del>	
Salary/Fringe Benefits	\$39,764,569	31.8%	41.6%	0.76	38.8%	0.82	40.1%	0.79	34.0%	0.9
Supplies & Services	\$78,288,429	62.6%	52.7%	1.19	53.3%	1.17	54.4%	1.15	59.9%	1.0
Capital Component	\$7,032,360	5.6%	5.7%	0.98	7.9%	0.71	5.5%	1.02	6.1%	0.9
Fiscal Statistics	Ψ,,σο2,σοσι							!		
Operating Margin (%)		1.4%	6.4%	0.22	9.2%	0.15	5.0%	0.28	7.7%	0.1
Total Hospital Net Income (9	%)	1.4%	7.1%	0.20	8.1%	0.17	5.8%	0.24	10.0%	0.1
Return on Equity (%)	,	1.7%	3.1%	0.55	4.9%	0.34	2.3%	0.73	11.5%	0.1
Current Ratio		3.8	2.9	1.32	12.4	0.31	2.8	1.35	4.2	0.9
Days in Net Patient Account	s Receivable	56.2	85.9	0.65	50.4	1.12	86.5	0.65	78.0	0.7
Average Payment Period	3 Receivable	29.3	125.5	0.23	31.3	0.94	128.9	0.23	34.1	0.8
Equity Financing (%)		75.9%	57.8%	1.31	85.9%	0.88	62.5%	1.21	76.7%	0.0
Long-Term Debt to Equity R	atio	0.0	0.4	N/A	0.1	N/A	0.3	N/A	0.0	N.
Times Interest Earned	allo	0.0	12.0	N/A	8.8	N/A	12.9	N/A	0.0	N,
Total Asset Turnover		1.2	0.4	2.80	0.6	1.96	0.4	3.03	1.1	1.0
Average Age of Plant (Years	•1	21.0	19.6	1.07	11.9	1.76	21.5	0.98	19.8	1.0
Increase (Decrease) Total N		-6.4%	3.9%	N/A	0.8%	N/A	0.2%	N/A	4.6%	N/
Outpatient Gross Revenue (		68.3%	67.6%	1.01	68.7%	0.99	74.2%	0.92	65.2%	1.0
Net Revenue Statistics	70 OF TOTAL OF IX)		07.070			0.99.		0.92		
Inpatient Net Revenue per D	)ischarge	\$10,837	\$19,469	0.56	\$14,690	0.74	\$12,524	0.87	\$12,304	0.8
Inpatient Net Revenue per D		\$2,022	\$3,859	0.52	\$3,206	0.63	\$2,770	0.73	\$2,420	0.0
Outpatient Net Revenue per	,	\$412	\$875	0.32	\$3,200 \$746	0.55	\$766	0.73	\$352	1.1
		ψ <del>4</del> 12	•	•	Ψ140	:				
Income State		C 0 C-		ssets	¢04.700			ties & Fun	d Balances	) FEO 4E
Gross Patient Revenue (GPR)	\$507,151,508		sh Equivalents		\$81,729		nt Liabilities		ֆε	9,553,45
ess Deductions	\$381,185,768		t Receivables		\$19,389,345		Term Debt		<b>^</b> 40	005.00
Net Patient Revenue	\$125,965,740	Other Rece	eivables		\$146,073		Liabilities			3,085,93
Plus Other Revenue	\$917,583			-4 (NI -4)	<b>#00 400 555</b>	Sub	total		\$25	5,639,38
Total Revenue	\$126,883,323		lings & Equipmer	nt (Net)	\$68,489,555				*	. 500 40
_ess Expenses	\$125,085,358	Other Asse	ets		\$18,092,854		stricted Fund Ba		\$80	),560,16
Non-Operating Gains/Losses	-\$3,798	Total Asset			<b>*</b> * * * * * * * * * * * * * * * * * *		icted Fund Bala		*	\$
Not Incomo	¢4 704 467	1-4-1 / 4	_		¢106 100 556			- 11-1	መፈርር	100 55

\$106,199,556 Total Liabilities & Fund Balance

\$106,199,556

## 333 Froedtert Community Hospital - Mequon

11421 N Port Washington Rd

Mequon, WI 53092

Fiscal Year: Type:

07/01 to 06/30 GMS

General Medical & Surgical

County: Analysis Area: Ozaukee Southeastern (2A)

Volume Group:

Control: Other Not-For-Profit

			All GMS Hospitals		Analysis Area 2A		Volume Group		FY 2023 vs.	
Selected Utilization Statistics		FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY	Ratio
		1 1 2023	value	Italio	value	Italio	value	Natio		Italio
Occupancy Rate (%) Adult Medical-Surgical		14.4%	61.5%	0.23	63.8%	0.23	13.7%	1.05	0.0%	N/A
Obstetrics		0.0%	41.1%	N/A	44.7%	N/A	0.0%	N/A	0.0%	N/A
Pediatrics		0.0%	67.0%	N/A	0.0%	N/A	95.3%	N/A	0.0%	N/A
Total Hospital		14.4%	61.6%	0.23	63.4%	0.23	19.0%	0.76	0.0%	N/A
Average Census (Patients)				Y/T/						
Adult Medical-Surgical		0.6	24.9	0.02	22.9	0.03	1.7	0.34	0.0	N/A
Obstetrics		0.0	5.0	N/A	5.1	N/A	0.0	N/A	0.0	N/A
Pediatrics		0.0	1.7	N/A	0.0	N/A	0.3	N/A	0.0	N/A
Total Hospital		0.6	44.9	0.01	42.7	0.01	2.5	0.23	0.0	N/A
Average Length of Stay (Days)		1						1		
Adult Medical-Surgical		2.4	4.5	0.52	4.3	0.54	3.5	0.68	0.0	N/A
Obstetrics		0.0	2.4	N/A	2.3	N/A	0.0	N/A	0.0	N/A
Pediatrics		0.0	3.8	N/A	0.0	N/A	3.2	N/A	0.0	N/A
Total Hospital		2.4	4.9	0.49	4.5	0.53	4.4	0.53	0.0	N/A
Surgical Operations										
Inpatient		0	989	N/A	1,038	N/A	63	N/A	0	N/A
Outpatient		0	4,208	N/A	4,019	N/A	1,640	N/A	0	N/A
Inpatient as % of All Surgeries		0.0%	19.0%	N/A	20.5%	N/A	3.7%	N/A	0.0%	N/A
Outpatient Visits						0.00	45.400			
Non-Emergency Visits		2,524	131,799	0.02	117,094	0.02	15,186	0.17	0	N/A
Emergency Visits		5,857	16,822	0.35	18,746	0.31	3,910	1.50	0	N/A
Full-Time Equivalents (FTEs)					440	0.07	4.0			
Administrators		1.0	17.5	0.06	14.2	0.07 0.04	1.9 31.3	0.53	0.0	N/A
Nurses, Licensed		8.1	232.9	0.03	188.0	N/A		0.26	0.0	N/A
Ancillary Nursing Personnel		0.0	42.6	N/A	37.4 333.2	0.04	6.3 60.7	N/A	0.0	N/A
All Other Personnel		12.3	453.0	0.03	572.8	0.04	100.2	0.20	0.0	N/A
Total FTEs		21.4	746.0	0.03	372.0		100.2	0.21	0.0	N/A
FTEs per 100 Patient Census (Ad Administrators	justea)	9.2	12.3	0.75	10.1	0.91	12.8	0.71	0.0	N/A
Nurses, Licensed		74.4	163.8	0.75	134.3	0.55	213.7	0.71	0.0	N/A N/A
Ancillary Nursing Personnel		0.0	30.0	0.45 N/A	26.7	0.55 N/A	43.1	0.33 N/A	0.0	N/A
All Other Personnel		112.5	318.6	0.35	238.0	0.47	414.9	0.27	0.0	N/A
Total FTEs		196.1	524.6	0.37	409.2	0.48	684.6	0.27	0.0	N/A
Total Hospital:		Contract with:	024.0		care-certified S			Newborn		11//
Beds Set Up & Staffed	4	Health Maintenance			verage Beds Use		0	Bassin	•	0
Discharges	89	Organization (HMO)	Yes		ischarges	Ju	0	Total B		0
Inpatient Days	210	, ,			patient Days		0		orn Days	0
inpationt Days	210	Preferred Provider	.,		ipatient Days		U	INCANDO	un Days	U

Yes

Organization (PPO)

## 333 Froedtert Community Hospital - Mequon

Mequon, WI 53092

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care ´	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	4	89	210	14.4%	0.6	2.4
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	3	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	3	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	3	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0_	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	1	0	1.0	Surgical Personnel		0	0	0.0
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		3	2	3.6
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		0	0	0.0
Dental Hygienists	0	0	0.0	Occupational Therapists		0	0	0.0
Registered Nurses	7	4	8.1	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		0	0	0.0
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		0	0	0.0
Ancillary Nursing Personnel	0	0	0.0	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		3	4	4.6
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		4	2	4.0
Pharmacy Personnel	0	0	0.0					
Clinical Laboratory Personnel	0	0	0.0		Total	18	12	21.4

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

### 333 Froedtert Community Hospital - Mequon

Mequon, WI 53092	·		All GMS Hospitals		Analysis Are	ea	Volume G	roup	FY 2023	3 vs.
Selected Financial Statistics		FY 2023	Value	Ratio	2A Value	Ratio	1 Value	Ratio	FY	Ratio
Gross Revenue as % of Total (	Gross Patient Revenue									
Medicare	\$10,287,134	38.6%	48.2%	0.80	53.0%	0.73	44.4%	0.87	0.0%	N/A
Medical Assistance	\$4,199,182	15.7%	14.2%	1.11	11.4%	1.39	14.1%	1.11	0.0%	N/A
Commercial	\$11,510,602	43.2%	32.4%	1.33	32.8%	1.31	37.2%	1.16	0.0%	N/A
All Other	\$668,321	2.5%	5.2%	0.48	2.8%	0.90	4.3%	0.59	0.0%	N/A
Deductions as % of Total Gros	s Patient Revenue									
Medicare	\$8,617,025	32.3%	37.1%	0.87	43.5%	0.74	25.2%	1.28	0.0%	N/A
Medical Assistance	\$3,811,298	14.3%	11.2%	1.28	9.4%	1.53	10.0%	1.43	0.0%	N/A
Commercial	\$5,884,061	22.1%	14.9%	1.48	15.9%	1.39	12.1%	1.83	0.0%	N/A
Charity Care	\$93,340	0.4%	0.7%	0.48	0.8%	0.43	0.3%	1.05	0.0%	N/A
Bad Debt	\$521,875	2.0%	0.8%	2.31	0.9%	2.18	0.8%	2.35	0.0%	N/A
All Other	\$323,509	1.2%	3.1%	0.39	1.8%	0.69	3.5%	0.35	0.0%	N/A
Total Deductions	\$19,251,108	72.2%	67.9%	1.06	72.2%	1.00	51.9%	1.39	0.0%	N/A
Other Revenue & Net Gains or										
Other Revenue as % of Total		0.0%	6.4%	N/A	4.3%	N/A	3.9%	N/A	0.0%	N/A
Net Gains/Losses as % of Ne	et Income	0.0%	11.1%	N/A	N/A	N/A	5.4%	N/A	0.0%	N/A
Expenses as % of Total Expen										
Salary/Fringe Benefits	\$2,864,481	41.4%	41.6%	1.00	38.8%	1.07	47.1%	0.88	0.0%	N/A
Supplies & Services	\$3,465,951	50.2%	52.7%	0.95	53.3%	0.94	43.9%	1.14	0.0%	N/A
Capital Component	\$580,699	8.4%	5.7%	1.46	7.9%	1.06	9.0%	0.94	0.0%	N/A
Fiscal Statistics										
Operating Margin (%)		6.8%	6.4%	1.07	9.2%	0.74	7.7%	0.88	0.0%	N/A
Total Hospital Net Income (%	5)	6.8%	7.1%	0.96	8.1%	0.83	8.1%	0.83	0.0%	N/A
Return on Equity (%)	,	3.3%	3.1%	1.06	4.9%	0.66	8.5%	0.38	0.0%	N/A
Current Ratio		6.1	2.9	2.11	12.4	0.49	2.4	2.52	0.0	N/A
Days in Net Patient Accounts	Receivable	64.7	85.9	0.75	50.4	1.28	60.0	1.08	0.0	N/A
Average Payment Period		13.1	125.5	0.10	31.3	0.42	45.4	0.29	0.0	N/A
Equity Financing (%)		98.5%	57.8%	1.71	85.9%	1.15	37.9%	2.60	0.0%	N/A
Long-Term Debt to Equity Ra	ntio	0.0	0.4	N/A	0.1	N/A	1.0	N/A	0.0	N/A
Times Interest Earned		0.0	12.0	N/A	8.8	N/A	7.3	N/A	0.0	N/A
Total Asset Turnover		0.5	0.4	1.12	0.6	0.79	1.0	0.46	0.0	N/A
Average Age of Plant (Years)	)	3.1	19.6	0.16	11.9	0.26	5.6	0.54	0.0	N/A
Increase (Decrease) Total Ne		0.0%	3.9%	N/A	0.8%	N/A	7.6%	N/A	0.0%	N/A
Outpatient Gross Revenue (		94.5%	67.6%	1.40	68.7%	1.37	83.4%	1.13	N/A	N/A
Net Revenue Statistics										
Inpatient Net Revenue per D	ischarge	\$9,081	\$19,469	0.47	\$14,690	0.62	\$20,257	0.45	\$0	N/A
Inpatient Net Revenue per D		\$3,690	\$3,859	0.96	\$3,206	1.15	\$3,306	1.12	\$0	N/A
Outpatient Net Revenue per		\$850	\$875	0.97	\$746	1.14	\$992	0.86	<b>\$</b> 0	N/A
Income State		;		sets	Ψ σ	1		-	d Balances	
Gross Patient Revenue (GPR)	\$26,665,239	Cash & Ca		3613	\$0	Curre	ent Liabilities	ties & i uii		\$226,420
Less Deductions	\$19,251,108		Cash & Cash Equivalents  Net Patient Receivables				Term Debt			\$0
Net Patient Revenue	\$7,414,131	Other Rece			\$1,313,607 \$0		· Liabilities			\$0 \$0
Plus Other Revenue	\$0	: Other Mede	Sivabica		φυ		ototal			\$226,420
Total Revenue	\$7,414,131	Land Ruile	lings & Equipmen	nt (Net)	\$14,067,794	Cut	, Colui			Ψ <b>∠∠</b> ∪, <del>+</del> ∠∪
Less Expenses	\$6,911,131	Other Asse		it (INCt)	\$62,040	Hnred	stricted Fund Ba	lance	<b>¢</b> 1 <i>p</i>	5,217,021
Non-Operating Gains/Losses	\$0,911,131 \$0	Culei Asse	, 13		Ψ02,040		icted Fund Bala		φι	3,217,021 \$0
Net Income	\$503,000	Total Asset	'e		¢15 //2 //1		Liabilities & Fun		¢1 <i>E</i>	ەە 5,443,441
Net Income	<del>გე</del> სა,000	Total Asset	.5		\$15,443,441	Total	LIADIIILIES & FUN	u balance	\$10	ا <del>44</del> 5,44 ا

### 074 Aspirus Merrill Hospital

601 Center Avenue South

Merrill, WI 54452 715-536-5511

Fiscal Year: Type:

Control:

07/01 to 06/30

GMS Critical Access Hospital

Other Not-For-Profit

County:

Lincoln

Analysis Area: No Volume Group: 2 North Central (6)

		All GMS Hospitals		Analysis Area 6		Volume Group 2		FY 2023 v	s. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	35.2%	61.5%	0.57	56.9%	0.62	19.5%	1.81	16.9%	2.08
Obstetrics	0.0%	41.1%	N/A	33.7%	N/A	12.6%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	64.1%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	35.2%	61.6%	0.57	51.1%	0.69	19.6%	1.79	16.9%	2.08
Average Census (Patients)									
Adult Medical-Surgical	4.2	24.9	0.17	14.9	0.28	2.6	1.63	4.7	0.89
Obstetrics	0.0	5.0	N/A	3.0	N/A	0.5	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	2.6	N/A	0.0	N/A	0.0	N/A
Total Hospital	4.2	44.9	0.09	28.6	0.15	2.9	1.46	4.7	0.89
Average Length of Stay (Days)									
Adult Medical-Surgical	3.8	4.5	0.83	4.7	0.81	3.6	1.04	4.6	0.83
Obstetrics	0.0	2.4	N/A	2.4	N/A	1.8	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	4.1	N/A	0.0	N/A	0.0	N/A
Total Hospital	3.8	4.9	0.78	4.1	0.91	3.2	1.17	5.0	0.76
Surgical Operations									
Inpatient	5	989	0.01	1,050	0.00	169	0.03	3	1.67
Outpatient	348	4,208	0.08	4,075	0.09	1,744	0.20	262	1.33
Inpatient as % of All Surgeries	1.4%	19.0%	0.07	20.5%	0.07	8.9%	0.16	1.1%	1.25
Outpatient Visits									
Non-Emergency Visits	9,302	131,799	0.07	89,194	0.10	28,500	0.33	3,161	2.94
Emergency Visits	6,228	16,822	0.37	12,167	0.51	5,439	1.15	10,725	0.58
Full-Time Equivalents (FTEs)									
Administrators	11.0	17.5	0.63	21.2	0.52	5.9	1.87	8.8	1.26
Nurses, Licensed	45.8	232.9	0.20	219.5	0.21	39.4	1.16	21.7	2.11
Ancillary Nursing Personnel	15.8	42.6	0.37	62.9	0.25	6.0	2.63	3.5	4.50
All Other Personnel	72.3	453.0	0.16	424.5	0.17	78.1	0.92	38.8	1.86
Total FTEs	144.8	746.0	0.19	728.1	0.20	129.4	1.12	72.7	1.99
FTEs per 100 Patient Census (Adjusted)									
Administrators	42.6	12.3	3.46	16.3	2.62	29.9	1.43	32.7	1.30
Nurses, Licensed	177.2	163.8	1.08	168.3	1.05	199.9	0.89	81.1	2.18
Ancillary Nursing Personnel	61.0	30.0	2.04	48.2	1.27	30.4	2.01	13.1	4.66
All Other Personnel	279.8	318.6	0.88	325.5	0.86	396.6	0.71	144.9	1.93
Total FTEs	560.5	524.6	1.07	558.3	1.00	656.8	0.85	271.8	2.06
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	Nursery:	
Beds Set Up & Staffed 12	Health Maintenance	е ,,	Α	verage Beds Us	ed	2	Bassi	nets	0

Total Hospital:	
Beds Set Up & Staffed	12
Discharges	407
Inpatient Days	1,542

ntract with:	
Health Maintenance	
Organization (HMO	)
Preferred Provider	
Organization (PPO)	)

	Medic
.,	Ave
Yes	Dis
	Inp
Yes	

icare-certified Swing Beds:		Newborn N	lursery:	
Average Beds Used	2	Bassine	ets	0
Discharges	42	Total Bi	rths	0
npatient Days	337	Newbor	n Days	0

# **074 Aspirus Merrill Hospital** Merrill, WI 54452

,		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	12	408	1,542	35.2%	4.2	3.8
Orthopedic	3	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	3	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	4	0		0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	3	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	4	0	0	0	0.0%	0.0	0.0
Burn Care	4	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	4	0	0	0	0.0%	0.0	0.0
Subacute care	4	0	0	0	0.0%	0.0	0.0
Other inpatient	4	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	11	0	11.0	Surgical Personnel		2	0	2.0
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		7	6	13.9
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		3	3	6.8
Dental Hygienists	0	0	0.0	Occupational Therapists		1	1	2.3
Registered Nurses	28	14	45.5	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		2	1	3.3
Licensed Practical Nurses	0	1	0.3	Physical Therapy Assistants/Aides		0	1	8.0
Ancillary Nursing Personnel	10	9	15.8	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		4	1	4.8
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		18	8	23.3
Pharmacy Personnel	3	1	4.1					
Clinical Laboratory Personnel	8	3	8.0		Total	99	50	144.8

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

### 074 Aspirus Merrill Hospital

Merrill, WI 54452			All GMS Ho	spitals	Analysis Are	ea	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	6 Value	Ratio	2 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$28,114,425	47.2%	48.2%	0.98	51.9%	0.91	47.8%	0.99	46.9%	1.01
Medical Assistance	\$10,953,270	18.4%	14.2%	1.29	13.6%	1.35	12.9%	1.43	19.1%	0.96
Commercial	\$16,815,674	28.2%	32.4%	0.87	28.8%	0.98	35.2%	0.80	28.3%	1.00
All Other	\$3,698,942	6.2%	5.2%	1.19	5.7%	1.09	4.2%	1.48	5.8%	1.08
Deductions as % of Total Gros	ss Patient Revenue									
Medicare	\$16,048,141	26.9%	37.1%	0.73	38.3%	0.70	28.9%	0.93	26.7%	1.01
Medical Assistance	\$8,135,419	13.7%	11.2%	1.22	10.8%	1.27	8.0%	1.70	12.2%	1.12
Commercial	\$4,883,073	8.2%	14.9%	0.55	10.2%	0.81	13.7%	0.60	16.1%	0.51
Charity Care	\$707,875	1.2%	0.7%	1.63	0.5%	2.47	0.6%	2.10	1.7%	0.71
Bad Debt	\$296,643	0.5%	0.8%	0.59	0.7%	0.75	0.8%	0.60	2.0%	0.25
All Other	\$2,773,742	4.7%	3.1%	1.49	3.7%	1.25	5.2%	0.89	2.8%	1.65
Total Deductions	\$32,844,893	55.1%	67.9%	0.81	64.1%	0.86	57.3%	0.96	61.5%	0.90
Other Revenue & Net Gains of										
Other Revenue as % of Tota		0.7%	6.4%	0.11	3.3%	0.21	2.9%	0.24	3.3%	0.21
Net Gains/Losses as % of N		N/A	11.1%	N/A	43.0%	N/A	7.9%	N/A	N/A	N/A
Expenses as % of Total Exper										
Salary/Fringe Benefits	\$10,673,985	45.9%	41.6%	1.10	38.8%	1.18	41.9%	1.10	43.4%	1.06
Supplies & Services	\$10,812,539	46.5%	52.7%	0.88	56.2%	0.83	51.7%	0.90	49.0%	0.95
Capital Component	\$1,758,964	7.6%	5.7%	1.32	4.9%	1.54	6.4%	1.18	7.6%	0.99
Fiscal Statistics			<del></del>							
Operating Margin (%)		13.7%	6.4%	2.15	1.4%	9.56	12.9%	1.06	-26.5%	N/A
Total Hospital Net Income (%	6)	13.6%	7.1%	1.92	2.5%	5.50	13.9%	0.99	-26.4%	N/A
Return on Equity (%)	·,	28.3%	3.1%	9.24	0.6%	50.97	1.2%	24.13	-39.8%	N/A
Current Ratio		1.0	2.9	0.34	1.0	0.94	1.0	0.98	2.5	0.39
Days in Net Patient Accounts	s Receivable	50.1	85.9	0.58	174.2	0.29	442.3	0.11	74.9	0.67
Average Payment Period		66.5	125.5	0.53	378.0	0.18	1183.6	0.06	25.6	2.60
Equity Financing (%)		21.1%	57.8%	0.37	34.7%	0.61	33.2%	0.64	36.4%	0.58
Long-Term Debt to Equity Ra	atio	2.0	0.4	5.22	1.1	1.80	1.2	1.77	1.3	1.54
Times Interest Earned		22.7	12.0	1.89	5.7	3.99	46.5	0.49	-38.9	N/A
Total Asset Turnover		2.1	0.4	4.85	0.2	9.37	0.1	24.77	1.5	1.38
Average Age of Plant (Years	)	1.9	19.6	0.10	39.8	0.05	99.6	0.02	1.0	1.96
Increase (Decrease) Total N		32.5%	3.9%	8.25	3.0%	10.75	20.1%	1.62	0.9%	35.22
Outpatient Gross Revenue (		82.1%	67.6%	1.22	73.4%	1.12	85.5%	0.96	83.8%	0.98
Net Revenue Statistics	70 OI 10tal OI 117	02.170	07.070			!:! <del>5</del>		0.00		0.00
Inpatient Net Revenue per D	ischarge	\$9,615	\$19,469	0.49	\$16,243	0.59	\$16,973	0.57	\$12.287	0.78
Inpatient Net Revenue per D		\$1,994	\$3,859	0.52	\$3,215	0.62	\$3,576	0.56	\$2,581	0.77
Outpatient Net Revenue per		\$1,458	\$875	1.67	\$1,234	1.18	\$948	1.54	\$966	1.51
		ψ1, <del>1</del> 30		•	Ψ1,204	; 1.10	•			1.01
Income State		Cook & Co		sets	\$1.076	Curre		ities & Fun	d Balances	0.000.775
Gross Patient Revenue (GPR)  Less Deductions	\$59,582,313		sh Equivalents Receivables		* /		ent Liabilities			3,960,775
	\$32,844,893	· ·			\$3,669,665	, –	Term Debt			5,610,042
Net Patient Revenue	\$26,737,420	Other Rece	eivables		\$0		Liabilities			\$683,564
Plus Other Revenue	\$188,416	land Della	lingo O Faulinasas	ot (NIat)	<b>ቀ</b> ስ ስዕዕ ስዕዕ	Sur	ototal		\$10	0,254,381
Total Revenue	\$26,925,835		lings & Equipmer	ıı (ivet)	\$9,088,630	l lane	atriated Frank De	lanas	Φ.	742 005
Less Expenses	\$23,245,488	Other Asse	ะเร		\$238,845		stricted Fund Ba		\$2	2,743,835
Non-Operating Gains/Losses	-\$5,892	Tatel A	_		£40,000,040		icted Fund Bala		<b>64</b> 6	\$0
Net Income	\$3,674,455	Total Asset	S		\$12,998,216	iotal	Liabilities & Fur	ia Balance	\$12	2,998,216

### 316 Ascension Columbia St. Mary's Hospital Milwaukee

2301 N. Lake Drive Milwaukee, WI 53211 Fiscal Year: Type:

07/01 to 06/30

County: Analysis Area:

Milwaukee Milwaukee County (2B)

GMS General Medical & Surgical

Volume Group:

Willwaukee, WI 332 I I	C	serierai Medicai & Surgicai	volume Group.	
414-961-3300	Control: F	Religious Organization		
	All GMS Hospitals	Analysis Area	Volume Group	FY 2023 vs.

		All GMS Ho	spitals	Analysis 2B	Area	Volume G 7	roup	FY 2023 vs	. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	136.9%	61.5%	2.23	76.0%	1.80	75.8%	1.81	59.9%	2.29
Obstetrics	52.9%	41.1%	1.29	50.2%	0.31	51.5%	1.03	55.2%	0.96
Pediatrics	0.0%	67.0%	N/A	92.5%	N/A	55.6%	N/A	0.0%	N/A
Total Hospital	104.3%	61.6%	1.69	76.0%	1.37	70.4%	1.48	62.8%	1.66
Average Census (Patients)									
Adult Medical-Surgical	105.4	24.9	4.23	84.6	1.25	100.5	1.05	125.7	0.84
Obstetrics	15.3	5.0	3.06	19.6	0.78	13.4	1.15	18.2	0.84
Pediatrics	0.0	1.7	N/A	9.0	N/A	4.8	N/A	0.0	N/A
Total Hospital	162.7	44.9	3.62	130.7	1.25	190.9	0.85	194.0	0.84
Average Length of Stay (Days)									
Adult Medical-Surgical	6.6	4.5	1.45	5.4	1.21	4.8	1.36	6.9	0.95
Obstetrics	2.5	2.4	1.02	2.6	0.94	2.5	0.98	2.5	0.98
Pediatrics	0.0	3.8	N/A	3.4	N/A	4.2	N/A	0.0	N/A
Total Hospital	6.3	4.9	1.30	6.0	1.05	5.2	1.21	6.5	0.97
Surgical Operations									
Inpatient	2,060	989	2.08	2,630	0.78	3,644	0.57	2,093	0.98
Outpatient	2,733	4,208	0.65	5,126	0.53	11,922	0.23	3,416	0.80
Inpatient as % of All Surgeries	43.0%	19.0%	2.26	33.9%	1.27	23.4%	1.84	38.0%	1.13
Outpatient Visits									
Non-Emergency Visits	649,938	131,799	4.93	218,170	2.98	419,931	1.55	664,204	0.98
Emergency Visits	45,115	16,822	2.68	34,394	1.31	42,605	1.06	43,707	1.03
Full-Time Equivalents (FTEs)									
Administrators	89.4	17.5	5.11	42.7	2.09	59.1	1.51	105.9	0.84
Nurses, Licensed	512.8	232.9	2.20	550.7	0.93	886.0	0.58	565.1	0.91
Ancillary Nursing Personnel	84.0	42.6	1.97	120.2	0.70	175.9	0.48	27.8	3.02
All Other Personnel	964.6	453.0	2.13	947.6	1.02	1,728.4	0.56	1,084.0	0.89
Total FTEs	1,650.7	746.0	2.21	1,661.2	0.99	2,849.5	0.58	1,782.8	0.93
FTEs per 100 Patient Census (Adjusted)									
Administrators	24.0	12.3	1.95	14.4	1.67	11.2	2.14	26.6	0.90
Nurses, Licensed	137.7	163.8	0.84	185.1	0.74	167.8	0.82	141.8	0.97
Ancillary Nursing Personnel	22.6	30.0	0.75	40.4	0.56	33.3	0.68	7.0	3.23
All Other Personnel	259.0	318.6	0.81	318.5	0.81	327.4	0.79	272.1	0.95
Total FTEs	443.2	524.6	0.84	558.3	0.79	539.8	0.82	447.5	0.99

156
9,447
59,380

Contract with: Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

Yes Yes

Medicare-certified Swing Beds: Average Beds Used Newborn Nursery: 0 **Bassinets** 15 Discharges 0 2,099 **Total Births** Inpatient Days 0 Newborn Days 3,521

## 316 Ascension Columbia St. Mary's Hospital Milwaukee

Milwaukee, WI 53211

•		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	77	5,832	38,471	136.9%	105.4	6.6
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	4	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	29	2,274	5,599	52.9%	15.3	2.5
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	2	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	36	1,062	11,635	88.5%	31.9	11.0
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	1	14	279	3,675	71.9%	10.1	13.2
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	86	16	89.4	Surgical Personnel		27	10	29.2
Physicians & Dentists	118	25	131.4	Radiological Services Personnel		58	26	59.6
Medical & Dental Residents	9	0	9.0	Respiratory Therapists		23	14	28.1
Dental Hygienists	2	15	14.6	Occupational Therapists		7	9	8.9
Registered Nurses	382	268	472.0	Occupational Therapy Assistants/Aides		1	0	1.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		8	8	10.4
Licensed Practical Nurses	7	2	8.3	Physical Therapy Assistants/Aides		1	5	2.3
Ancillary Nursing Personnel	56	153	84.0	Recreational Therapists		0	0	0.0
Physician Assistants	28	4	30.0	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	26	11	32.5	Psychologists		4	1	4.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		17	6	19.2
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		161	42	171.5
Health Info Mgmt-Administrators/Technicians	9	1	9.8	All Other Personnel		191	57	217.4
Pharmacy Personnel	54	15	57.1					
Clinical Laboratory Personnel	0	0	0.0		Total	1,422	716	1,650.7

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

### 316 Ascension Columbia St. Mary's Hospital Milwaukee

Milwaukee, WI 53211			All GMS Ho	spitals	Analysis Are	a	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	2B Value	Ratio	7 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$788,155,215	50.2%	48.2%	1.04	47.5%	1.06	48.7%	1.03	49.0%	1.02
Medical Assistance	\$360,489,811	22.9%	14.2%	1.62	20.6%	1.11	13.0%	1.77	23.7%	0.97
Commercial	\$391,965,621	25.0%	32.4%	0.77	29.1%	0.86	32.4%	0.77	25.0%	1.00
All Other	\$30,234,836	1.9%	5.2%	0.37	2.7%	0.70	5.9%	0.33	2.3%	0.83
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$627,817,067	40.0%	37.1%	1.08	38.0%	1.05	38.0%	1.05	38.7%	1.03
Medical Assistance	\$281,154,455	17.9%	11.2%	1.60	16.0%	1.12	10.4%	1.71	18.4%	0.98
Commercial	\$217,696,747	13.9%	14.9%	0.93	14.2%	0.97	15.8%	0.88	13.5%	1.03
Charity Care	\$16,026,608	1.0%	0.7%	1.40	1.0%	1.07	0.8%	1.27	1.5%	0.69
Bad Debt	\$19,596,356	1.2%	0.8%	1.47	0.8%	1.64	0.8%	1.61	1.5%	0.8
All Other	\$10,663,325	0.7%	3.1%	0.22	1.4%	0.48	3.4%	0.20	0.5%	1.25
Total Deductions	\$1,172,954,558	74.7%	67.9%	1.10	71.4%	1.05	69.2%	1.08	74.2%	1.0
Other Revenue & Net Gains o										
Other Revenue as % of Tota		11.3%	6.4%	1.76	9.2%	1.23	7.4%	1.54	7.6%	1.49
Net Gains/Losses as % of N	let Income	95.6%	11.1%	8.64	N/A	N/A	7.6%	12.64	N/A	N/A
Expenses as % of Total Expenses	nses									
Salary/Fringe Benefits	\$122,580,339	26.8%	41.6%	0.64	33.3%	0.80	40.0%	0.67	30.3%	0.88
Supplies & Services	\$302,379,867	66.1%	52.7%	1.25	61.4%	1.08	54.9%	1.20	62.2%	1.06
Capital Component	\$32,793,762	7.2%	5.7%	1.25	5.3%	1.36	5.1%	1.41	7.5%	0.95
Fiscal Statistics										
Operating Margin (%)		-2.1%	6.4%	N/A	9.2%	N/A	5.8%	N/A	-7.8%	0.27
Total Hospital Net Income (9	%)	-85.3%	7.1%	N/A	5.8%	N/A	6.3%	N/A	-7.4%	11.52
Return on Equity (%)	,	-67.1%	3.1%	N/A	4.0%	N/A	4.7%	N/A	-6.0%	11.13
Current Ratio		4.9	2.9	1.72	13.4	0.37	5.7	0.87	3.0	1.64
Days in Net Patient Account	s Receivable	52.1	85.9	0.61	55.9	0.93	57.7	0.90	61.3	0.85
Average Payment Period		27.9	125.5	0.22	25.4	1.10	46.2	0.60	40.8	0.68
Equity Financing (%)		65.9%	57.8%	1.14	88.1%	0.75	72.7%	0.91	76.6%	0.86
Long-Term Debt to Equity R	atio	0.0	0.4	N/A	0.1	N/A	0.2	N/A	0.0	N/A
Times Interest Earned		0.0	12.0	N/A	9.8	N/A	12.2	N/A	1,442,466.0	N/A
Total Asset Turnover		1.4	0.4	3.34	0.7	1.98	0.7	1.93	0.8	1.76
Average Age of Plant (Years	s)	14.8	19.6	0.75	13.4	1.10	13.4	1.10	14.1	1.04
Increase (Decrease) Total N		0.8%	3.9%	0.20	2.3%	0.35	3.5%	0.23	1.4%	0.57
Outpatient Gross Revenue (		56.2%	67.6%	0.83	56.1%	1.00	62.1%	0.90	51.0%	1.10
Net Revenue Statistics										
Inpatient Net Revenue per D	Discharge	\$20,932	\$19,469	1.08	\$27,430	0.76	\$22,156	0.94	\$19,812	1.06
Inpatient Net Revenue per D	•	\$3,319	\$3,859	0.86	\$4,579	0.72	\$4,083	0.81	\$3,028	1.10
Outpatient Net Revenue per	•	\$316	\$875	0.36	\$907	0.35	\$987	0.32	\$286	1.10
Income State	ement	1	Δο	sets	*	:	l iahili	itios & Fur	nd Balances	
Gross Patient Revenue (GPR)	\$1,570,845,483	Cash & Ca	sh Equivalents	3613	\$259,255	Curre	nt Liabilities	ilies & i ui		2,823,040
Less Deductions	\$1,172,954,558		Receivables		\$56,837,245		Term Debt		ΨΟ2	\$020,0 <del>4</del> 0
Net Patient Revenue	\$397,890,925	Other Rece			\$1,695,688		Liabilities		\$7/	ىر 4,364,549
Plus Other Revenue	\$50,617,299	Culci Nece	rivabics		ψ1,033,000		total			7,187,589
Total Revenue	\$448,508,224	Land Ruile	lings & Equipmer	nt (Net)	\$145,519,700	: Cur	iolai		φ107	, 107,308
Less Expenses	\$457,753,968	Other Asse		it (INCL)	\$143,319,700	Unros	stricted Fund Ba	lance	¢20.7	7,014,681
Non-Operating Gains/Losses		Culci Asse			ψ105,050,302		icted Fund Bala		φ207	
Net Income	-\$201,487,463	Total Asset	c		\$314,202,270		เcted Fund Baia Liabilities & Fun		<b>¢</b> 247	\$0 1,202,270
INCL INCOME	-\$210,733,207	Total Asset	5		φ314,2U2,2/U	Total	LIADIIIII <del>US</del> & FUN	iu balance	<b>Φ314</b>	+,202,270

### 086 Ascension SE Wisconsin Hospital - St. Joseph Campus

5000 West Chambers Street Milwaukee, WI 53210

414-447-2000

Fiscal Year: 07/01 to 06/30

Control:

Type: GMS

General Medical & Surgical Religious Organization

County: Milwaukee

Analysis Area: Milwaukee County (2B)

Volume Group: 5

		All GMS Ho	spitals	Analysis 2B	Area	Volume G 5	roup	FY 2023 vs. 2022	
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	116.5%	61.5%	1.90	76.0%	1.53	54.8%	2.13	124.7%	0.93
Obstetrics	74.3%	41.1%	1.81	50.2%	0.22	34.5%	2.15	43.3%	1.72
Pediatrics	0.0%	67.0%	N/A	92.5%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	103.2%	61.6%	1.68	76.0%	1.36	59.6%	1.73	75.3%	1.37
Average Census (Patients)									
Adult Medical-Surgical	23.3	24.9	0.93	84.6	0.28	15.8	1.47	29.9	0.78
Obstetrics	11.1	5.0	2.23	19.6	0.57	2.9	3.80	11.3	0.99
Pediatrics	0.0	1.7	N/A	9.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	60.9	44.9	1.36	130.7	0.47	29.6	2.06	69.3	0.88
Average Length of Stay (Days)									
Adult Medical-Surgical	4.8	4.5	1.06	5.4	0.88	4.2	1.16	5.1	0.95
Obstetrics	2.5	2.4	1.03	2.6	0.96	2.3	1.08	2.5	1.02
Pediatrics	0.0	3.8	N/A	3.4	N/A	0.0	N/A	0.0	N/A
Total Hospital	5.2	4.9	1.07	6.0	0.86	4.4	1.18	5.5	0.95
Surgical Operations									
Inpatient	362	989	0.37	2,630	0.14	409	0.88	404	0.90
Outpatient	730	4,208	0.17	5,126	0.14	2,735	0.27	873	0.84
Inpatient as % of All Surgeries	33.2%	19.0%	1.74	33.9%	0.98	13.0%	2.55	31.6%	1.05
Outpatient Visits									
Non-Emergency Visits	79,204	131,799	0.60	218,170	0.36	92,528	0.86	79,313	1.00
Emergency Visits	57,339	16,822	3.41	34,394	1.67	17,976	3.19	60,185	0.95
Full-Time Equivalents (FTEs)									
Administrators	15.3	17.5	0.87	42.7	0.36	12.7	1.20	16.3	0.94
Nurses, Licensed	197.4	232.9	0.85	550.7	0.36	137.2	1.44	198.5	0.99
Ancillary Nursing Personnel	41.3	42.6	0.97	120.2	0.34	29.9	1.38	42.1	0.98
All Other Personnel	204.6	453.0	0.45	947.6	0.22	239.1	0.86	188.9	1.08
Total FTEs	458.5	746.0	0.61	1,661.2	0.28	418.9	1.09	445.8	1.03
FTEs per 100 Patient Census (Adjusted)									
Administrators	10.9	12.3	0.88	14.4	0.76	10.9	1.00	11.0	0.99
Nurses, Licensed	140.1	163.8	0.86	185.1	0.76	117.7	1.19	133.8	1.05
Ancillary Nursing Personnel	29.3	30.0	0.98	40.4	0.73	25.6	1.14	28.4	1.03
All Other Personnel	145.2	318.6	0.46	318.5	0.46	205.0	0.71	127.3	1.14
Total FTEs	325.5	524.6	0.62	558.3	0.58	359.2	0.91	300.5	1.08
Total Hospital:	Contract with:		Medi	care-certified Sv	wina Beds:		Newborn	Nursery:	-

Total Hospital:	
Beds Set Up & Staffed	59
Discharges	4,297
Inpatient Days	22,234

Contract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

Yes

Yes

Medicare-certified Swing Beds: Average Beds Used Discharges Inpatient Days Newborn Nursery:0Bassinets120Total Births1,4840Newborn Days2,246

## 086 Ascension SE Wisconsin Hospital - St. Joseph Campus

Milwaukee, WI 53210

,	Level of	Beds Set Up & Staffed	Discharges &	Patient Days	Occupancy	Average Census	Average Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical					, ,	,	` •
Adult Medical-Surgical, Acute	1	20	1,768	8,506	116.5%	23.3	4.8
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	4	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	15	1,623	4,069	74.3%	11.1	2.5
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	2	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	4	0	0	0	0.0%	0.0	0.0
Burn Care	3	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	12	628	4,238	96.8%	11.6	6.7
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	1	12	274	5,421	123.8%	14.9	19.8
Other Intensive Care	2	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	2	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	14	2	15.3	Surgical Personnel		10	4	12.3
Physicians & Dentists	0	1	0.0	Radiological Services Personnel		22	14	27.2
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		13	14	17.5
Dental Hygienists	0	0	0.0	Occupational Therapists		2	3	2.5
Registered Nurses	138	106	188.4	Occupational Therapy Assistants/Aides		1	0	1.0
Certified Nurse Midwives	2	0	2.0	Physical Therapists		2	5	2.0
Licensed Practical Nurses	4	0	4.0	Physical Therapy Assistants/Aides		0	0	0.0
Ancillary Nursing Personnel	31	36	41.3	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	2	0	2.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		6	6	7.6
Clinical Nurse Specialists	1	0	1.0	All Other Health Professionals		30	10	32.6
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		53	9	57.8
Pharmacy Personnel	24	14	25.8					
Clinical Laboratory Personnel	3	4	5.2		Total	371	229	458.5

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

### 086 Ascension SE Wisconsin Hospital - St. Joseph Campus

Milwaukee, WI 53210		All GMS Hospitals		spitals	Analysis Area		Volume Group		FY 2023 vs. 2022		
Selected Financial Statistics		FY 2023	Value	Ratio	2B Value	Ratio	5 Value	Ratio	FY 2022	Ratio	
Gross Revenue as % of Total	Gross Patient Revenue										
Medicare	\$103,565,656	25.9%	48.2%	0.54	47.5%	0.54	51.3%	0.50	26.6%	0.97	
Medical Assistance	\$240,079,012	60.0%	14.2%	4.22	20.6%	2.91	15.3%	3.91	58.9%	1.02	
Commercial	\$48,930,411	12.2%	32.4%	0.38	29.1%	0.42	29.5%	0.41	12.5%	0.97	
All Other	\$7,671,180	1.9%	5.2%	0.37	2.7%	0.70	3.8%	0.50	1.9%	1.00	
Deductions as % of Total Gro											
Medicare	\$77,333,299	19.3%	37.1%	0.52	38.0%	0.51	39.7%	0.49	19.6%	0.99	
Medical Assistance	\$169,887,355	42.4%	11.2%	3.79	16.0%	2.66	12.1%	3.51	40.6%	1.05	
Commercial	\$20,491,054	5.1%	14.9%	0.34	14.2%	0.36	13.1%	0.39	5.5%	0.93	
Charity Care	\$5,528,158	1.4%	0.7%	1.89	1.0%	1.45	0.8%	1.69	1.3%	1.04	
Bad Debt	\$4,717,175	1.2%	0.8%	1.39	0.8%	1.55	1.2%	0.99	1.1%	1.04	
All Other	\$2,502,313	0.6%	3.1%	0.20	1.4%	0.44	2.2%	0.28	0.8%	0.78	
Total Deductions	\$280,459,354	70.1%	67.9%	1.03	71.4%	0.98	69.2%	1.01	68.9%	1.02	
Other Revenue & Net Gains o	r Losses			1							
Other Revenue as % of Tota	al Revenue	3.4%	6.4%	0.53	9.2%	0.37	3.8%	0.88	2.8%	1.21	
Net Gains/Losses as % of N	let Income	5.6%	11.1%	0.50	N/A	N/A	15.2%	0.37	157.5%	0.04	
Expenses as % of Total Exper	nses										
Salary/Fringe Benefits	\$49,909,028	37.3%	41.6%	0.90	33.3%	1.12	40.1%	0.93	38.7%	0.96	
Supplies & Services	\$81,336,359	60.8%	52.7%	1.15	61.4%	0.99	54.4%	1.12	59.4%	1.02	
Capital Component	\$2,512,238	1.9%	5.7%	0.33	5.3%	0.36	5.5%	0.34	1.9%	1.00	
Fiscal Statistics											
Operating Margin (%)		-7.9%	6.4%	N/A	9.2%	N/A	5.0%	N/A	-0.3%	28.57	
Total Hospital Net Income (9	%)	-8.4%	7.1%	N/A	5.8%	N/A	5.8%	N/A	0.5%	N/A	
Return on Equity (%)	•	-16.8%	3.1%	N/A	4.0%	N/A	2.3%	N/A	1.0%	N/A	
Current Ratio		3.3	2.9	1.13	13.4	0.24	2.8	1.16	1.3	2.45	
Days in Net Patient Accounts Receivable		32.3	85.9	0.38	55.9	0.58	86.5	0.37	35.0	0.93	
Average Payment Period		23.5	125.5	0.19	25.4	0.92	128.9	0.18	61.8	0.38	
Equity Financing (%)		20.5%	57.8%	0.35	88.1%	0.23	62.5%	0.33	3.0%	6.91	
Long-Term Debt to Equity R	atio	0.0	0.4	N/A	0.1	N/A	0.3	N/A	0.0	N/A	
Times Interest Earned		0.0	12.0	N/A	9.8	N/A	12.9	N/A	0.0	N/A	
Total Asset Turnover		2.0	0.4	4.71	0.7	2.79	0.4	5.10	2.1	0.96	
Average Age of Plant (Years	s)	7.5	19.6	0.38	13.4	0.56	21.5	0.35	7.0	1.07	
Increase (Decrease) Total N		-11.2%	3.9%	N/A	2.3%	N/A	0.2%	N/A	-1.4%	7.73	
Outpatient Gross Revenue (	% of Total GPR)	56.7%	67.6%	0.84	56.1%	1.01	74.2%	0.76	53.7%	1.06	
Net Revenue Statistics											
Inpatient Net Revenue per D	Discharge	\$14,534	\$19,469	0.75	\$27,430	0.53	\$12,524	1.16	\$15,468	0.94	
Inpatient Net Revenue per D		\$2,804	\$3,859	0.73	\$4,579	0.61	\$2,770	1.01	\$2,861	0.98	
Outpatient Net Revenue per	•	\$454	\$875	0.52	\$907	0.50	\$766	0.59	\$487	0.93	
Income State	ement		As	sets		;	l iabili	ties & Fun	d Balances		
Gross Patient Revenue (GPR)	\$400,246,259	Cash & Cash Equivalents  Net Patient Receivables  Other Receivables			\$101,510	Current Liabilities			8,458,535		
Less Deductions	\$280,459,354				\$10,611,559	Long-Term Debt			Ψ.	\$0	
Net Patient Revenue	\$119,786,905				\$255,318	Other Liabilities		\$40,562,918			
Plus Other Revenue	\$4,178,554	: Other Necelyables					Subtotal			\$49,021,453	
Total Revenue	\$123,965,461	Land Build	lings & Equipmen	nt (Net)	\$33,101,054	Cub			Ψτο	,,52 1, <del>1</del> 00	
Less Expenses	\$133,757,625	Other Asse		(1101)	\$17,578,861	· ·			\$10	2,626,849	
Non-Operating Gains/Losses	-\$579,038	Curo Assets			ψ11,010,001	Restricted Fund Balance			\$12,020,049		
Net Income	-\$10,371,202	Total Assets			\$61,648,302	Total Liabilities & Fund Balance			\$61	1,648,302	
1401 IIIOOIIIO	-ψ10,571,202	I Oldi Assel	J		ΨΟ1,040,302	Iotal		u Dalai ICE	φυι	1,070,002	

# 085 Ascension St. Francis Hospital

3237 South 16th Street Milwaukee, WI 53215 414-647-5000 Fiscal Year: Type:

Control:

07/01 to 06/30 GMS County: Analysis Area: Milwaukee Milwaukee County (2B)

General Medical & Surgical

Religious Organization

Volume Group: 5

		All GMS Hospitals Analysis Area		Volume Group		FY 2023 vs. 2022			
				2B		5			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	2.3%	61.5%	0.04	76.0%	0.03	54.8%	0.04	0.8%	2.80
Obstetrics	0.0%	41.1%	N/A	50.2%	N/A	34.5%	N/A	73.1%	0.00
Pediatrics	0.0%	67.0%	N/A	92.5%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	151.1%	61.6%	2.45	76.0%	1.99	59.6%	2.54	104.7%	1.44
Average Census (Patients)									
Adult Medical-Surgical	0.3	24.9	0.01	84.6	0.00	15.8	0.02	0.2	1.82
Obstetrics	0.0	5.0	N/A	19.6	N/A	2.9	N/A	2.9	0.00
Pediatrics	0.0	1.7	N/A	9.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	39.3	44.9	0.87	130.7	0.30	29.6	1.33	56.6	0.69
Average Length of Stay (Days)									
Adult Medical-Surgical	1.4	4.5	0.31	5.4	0.26	4.2	0.34	1.5	0.93
Obstetrics	2.2	2.4	0.90	2.6	0.84	2.3	0.94	2.6	0.83
Pediatrics	0.0	3.8	N/A	3.4	N/A	0.0	N/A	0.0	N/A
Total Hospital	5.4	4.9	1.11	6.0	0.90	4.4	1.23	5.6	0.95
Surgical Operations									
Inpatient	312	989	0.32	2,630	0.12	409	0.76	375	0.83
Outpatient	821	4,208	0.20	5,126	0.16	2,735	0.30	751	1.09
Inpatient as % of All Surgeries	27.5%	19.0%	1.45	33.9%	0.81	13.0%	2.12	33.3%	0.83
Outpatient Visits									
Non-Emergency Visits	95,811	131,799	0.73	218,170	0.44	92,528	1.04	94,169	1.02
Emergency Visits	37,220	16,822	2.21	34,394	1.08	17,976	2.07	39,093	0.95
Full-Time Equivalents (FTEs)									
Administrators	20.6	17.5	1.18	42.7	0.48	12.7	1.62	17.0	1.21
Nurses, Licensed	103.4	232.9	0.44	550.7	0.19	137.2	0.75	121.4	0.85
Ancillary Nursing Personnel	24.5	42.6	0.58	120.2	0.20	29.9	0.82	35.9	0.68
All Other Personnel	194.7	453.0	0.43	947.6	0.21	239.1	0.81	190.4	1.02
Total FTEs	343.3	746.0	0.46	1,661.2	0.21	418.9	0.82	364.7	0.94
FTEs per 100 Patient Census (Adjusted)									
Administrators	11.9	12.3	0.97	14.4	0.83	10.9	1.09	8.5	1.41
Nurses, Licensed	59.6	163.8	0.36	185.1	0.32	117.7	0.51	60.4	0.99
Ancillary Nursing Personnel	14.1	30.0	0.47	40.4	0.35	25.6	0.55	17.9	0.79
All Other Personnel	112.2	318.6	0.35	318.5	0.35	205.0	0.55	94.7	1.18
Total FTEs	197.9	524.6	0.38	558.3	0.35	359.2	0.55	181.5	1.09

Total Hospital:	
Beds Set Up & Staffed	26
Discharges	2,664
Inpatient Days	14,340

Contract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

Yes

Yes

Medicare-certified Swing Beds: Average Beds Used Discharges Inpatient Days Newborn Nursery:

0 Bassinets 0
0 Total Births 104
0 Newborn Days 175

# **085 Ascension St. Francis Hospital** Milwaukee, WI 53215

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	15	88	124	2.3%	0.3	1.4
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	3	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	4	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	3	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	121	264	0.0%	0.7	2.2
Psychiatric	1	7	532	2,329	91.2%	6.4	4.4
Alcoholism/chemical dependency	2	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	3	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	4	241	2,249	154.0%	6.2	9.3
Step-Down (Special Care)	1	0	1,682	9,374	0.0%	25.7	5.6
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	20	1	20.6	Surgical Personnel		6	2	6.0
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		18	13	25.0
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		9	6	11.4
Dental Hygienists	0	0	0.0	Occupational Therapists		2	10	6.2
Registered Nurses	84	46	103.4	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		10	11	14.6
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		0	0	0.0
Ancillary Nursing Personnel	20	19	24.5	Recreational Therapists		0	1	8.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	0	0	0.0	Psychologists		1	2	2.7
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		2	2	2.8
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		21	3	23.1
Health Info Mgmt-Administrators/Technicians	11	2	12.7	All Other Personnel		46	15	53.9
Pharmacy Personnel	21	7	23.1					
Clinical Laboratory Personnel	0	0	0.0		Total	282	142	343.3

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

# 085 Ascension St. Francis Hospital

Milwaukee, WI 53215			All GMS Hos	spitals	Analysis Are	a	Volume Group		FY 2023 vs. 2022	
Selected Financial Statistics		FY 2023	Value	Ratio	2B Value	Ratio	5 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$203,595,678	47.9%	48.2%	0.99	47.5%	1.01	51.3%	0.93	47.2%	1.01
Medical Assistance	\$121,678,549	28.6%	14.2%	2.01	20.6%	1.39	15.3%	1.87	29.1%	0.98
Commercial	\$81,619,591	19.2%	32.4%	0.59	29.1%	0.66	29.5%	0.65	18.7%	1.03
All Other	\$18,461,056	4.3%	5.2%	0.83	2.7%	1.58	3.8%	1.14	5.0%	0.86
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$153,150,358	36.0%	37.1%	0.97	38.0%	0.95	39.7%	0.91	35.2%	1.02
Medical Assistance	\$96,039,052	22.6%	11.2%	2.02	16.0%	1.41	12.1%	1.87	22.3%	1.01
Commercial	\$37,514,955	8.8%	14.9%	0.59	14.2%	0.62	13.1%	0.67	8.7%	1.01
Charity Care	\$14,869,292	3.5%	0.7%	4.79	1.0%	3.68	0.8%	4.27	3.7%	0.96
Bad Debt	\$5,983,170	1.4%	0.8%	1.66	0.8%	1.84	1.2%	1.19	1.8%	0.80
All Other	\$2,822,676	0.7%	3.1%	0.21	1.4%	0.47	2.2%	0.30	1.0%	0.66
Total Deductions	\$310,379,503	73.0%	67.9%	1.07	71.4%	1.02	69.2%	1.06	72.7%	1.00
Other Revenue & Net Gains of	•									
Other Revenue as % of Total		11.3%	6.4%	1.76	9.2%	1.22	3.8%	2.94	12.6%	0.89
Net Gains/Losses as % of N	let Income	2.2%	11.1%	0.20	N/A	N/A	15.2%	0.15	N/A	N/A
Expenses as % of Total Expe	nses									
Salary/Fringe Benefits	\$39,908,347	28.1%	41.6%	0.68	33.3%	0.84	40.1%	0.70	28.2%	1.00
Supplies & Services	\$97,312,736	68.5%	52.7%	1.30	61.4%	1.11	54.4%	1.26	68.5%	1.00
Capital Component	\$4,855,754	3.4%	5.7%	0.59	5.3%	0.65	5.5%	0.62	3.3%	1.03
Fiscal Statistics	•									
Operating Margin (%)		-9.7%	6.4%	N/A	9.2%	N/A	5.0%	N/A	-11.3%	0.86
Total Hospital Net Income (	%)	-9.9%	7.1%	N/A	5.8%	N/A	5.8%	N/A	-9.3%	1.06
Return on Equity (%)	•	-20.3%	3.1%	N/A	4.0%	N/A	2.3%	N/A	-14.8%	1.37
Current Ratio		2.7	2.9	0.96	13.4	0.20	2.8	0.98	1.5	1.78
Days in Net Patient Accoun	ts Receivable	40.3	85.9	0.47	55.9	0.72	86.5	0.47	46.2	0.87
Average Payment Period		24.9	125.5	0.20	25.4	0.98	128.9	0.19	49.0	0.51
Equity Financing (%)		61.2%	57.8%	1.06	88.1%	0.69	62.5%	0.98	58.0%	1.06
Long-Term Debt to Equity R	Ratio	0.0	0.4	N/A	0.1	N/A	0.3	N/A	0.0	N/A
Times Interest Earned		0.0	12.0	N/A	9.8	N/A	12.9	N/A	0.0	N/A
Total Asset Turnover		2.1	0.4	4.81	0.7	2.85	0.4	5.21	1.6	1.32
Average Age of Plant (Years	s)	7.4	19.6	0.38	13.4	0.55	21.5	0.34	6.2	1.19
Increase (Decrease) Total N	Net Patient Revenue	-5.6%	3.9%	N/A	2.3%	N/A	0.2%	N/A	-9.8%	0.57
Outpatient Gross Revenue	(% of Total GPR)	77.0%	67.6%	1.14	56.1%	1.37	74.2%	1.04	72.0%	1.07
Net Revenue Statistics										
Inpatient Net Revenue per I	Discharge	\$12,095	\$19,469	0.62	\$27,430	0.44	\$12,524	0.97	\$12,580	0.96
Inpatient Net Revenue per I	Day	\$2,210	\$3,859	0.57	\$4,579	0.48	\$2,770	0.80	\$2,241	0.99
Outpatient Net Revenue pe	r Visit	\$667	\$875	0.76	\$907	0.74	\$766	0.87	\$627	1.06
Income Stat	ement	:	As	sets		:	Liabili	ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$425,354,875	Cash & Ca	sh Equivalents		\$218,282	Curre	nt Liabilities		\$9	9,353,743
Less Deductions	\$310,379,503		t Receivables		\$12,694,376	Long-	Term Debt			\$0
Net Patient Revenue	\$114,975,372	Other Rece			\$909,490		Liabilities		\$15	5,124,052
Plus Other Revenue	\$14,582,718	:			. ,		total			1,477,795
Total Revenue	\$129,558,088	Land, Build	lings & Equipmen	nt (Net)	\$37,305,481					
Less Expenses	\$142,076,837	Other Asse		` '	\$11,891,415	•			\$38	3,541,247
Non-Operating Gains/Losses	-\$283,519				•	Restricted Fund Balance			,	\$0
Net Income	-\$12,802,268	Total Asset	s		\$63,019,044	Total	Liabilities & Fun	d Balance	\$63	3,019,042
	, , , , , , , , , , , , , , , , , , , ,				, , , , , , , , , , , , , , , , , , , ,			_	,,,,	

# 329 Ascension Wisconsin Hospital - Greenfield

4935 S 76th Street, Suite 100

Milwaukee, WI 53220 414-567-3211

Type:

Fiscal Year:

GMS General Medical & Surgical

01/01 to 12/31

County: Analysis Area: Milwaukee Milwaukee County (2B)

Volume Group:

		All GMS Hospitals		Analysis Area 2B		Volume Group 2		FY 2023	VS.
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	14.1%	61.5%	0.23	76.0%	0.19	19.5%	0.72	0.0%	N/A
Obstetrics	0.0%	41.1%	N/A	50.2%	N/A	12.6%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	92.5%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	14.1%	61.6%	0.23	76.0%	0.19	19.6%	0.72	0.0%	N/A
Average Census (Patients)									
Adult Medical-Surgical	1.1	24.9	0.05	84.6	0.01	2.6	0.43	0.0	N/A
Obstetrics	0.0	5.0	N/A	19.6	N/A	0.5	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	9.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	1.1	44.9	0.03	130.7	0.01	2.9	0.39	0.0	N/A
Average Length of Stay (Days)									
Adult Medical-Surgical	1.8	4.5	0.40	5.4	0.34	3.6	0.50	0.0	N/A
Obstetrics	0.0	2.4	N/A	2.6	N/A	1.8	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	3.4	N/A	0.0	N/A	0.0	N/A
Total Hospital	1.8	4.9	0.38	6.0	0.30	3.2	0.57	0.0	N/A
Surgical Operations									
Inpatient	0	989	N/A	2,630	N/A	169	N/A	0	N/A
Outpatient	0	4,208	N/A	5,126	N/A	1,744	N/A	0	N/A
Inpatient as % of All Surgeries	0.0%	19.0%	N/A	33.9%	N/A	8.9%	N/A	0.0%	N/A
Outpatient Visits									
Non-Emergency Visits	169	131,799	0.00	218,170	0.00	28,500	0.01	0	N/A
Emergency Visits	9,414	16,822	0.56	34,394	0.27	5,439	1.73	0	N/A
Full-Time Equivalents (FTEs)									
Administrators	0.0	17.5	N/A	42.7	N/A	5.9	N/A	0.0	N/A
Nurses, Licensed	10.2	232.9	0.04	550.7	0.02	39.4	0.26	0.0	N/A
Ancillary Nursing Personnel	0.0	42.6	N/A	120.2	N/A	6.0	N/A	0.0	N/A
All Other Personnel	15.9	453.0	0.04	947.6	0.02	78.1	0.20	0.0	N/A
Total FTEs	26.1	746.0	0.03	1,661.2	0.02	129.4	0.20	0.0	N/A
FTEs per 100 Patient Census (Adjusted)									
Administrators	0.0	12.3	N/A	14.4	N/A	29.9	N/A	0.0	N/A
Nurses, Licensed	48.4	163.8	0.30	185.1	0.26	199.9	0.24	0.0	N/A
Ancillary Nursing Personnel	0.0	30.0	N/A	40.4	N/A	30.4	N/A	0.0	N/A
All Other Personnel	75.9	318.6	0.24	318.5	0.24	396.6	0.19	0.0	N/A
Total FTEs	124.2	524.6	0.24	558.3	0.22	656.8	0.19	0.0	N/A
Total Hospital:	Contract with:		Medi	care-certified Sv	wing Beds:		Newborn N	lursery:	
Beds Set Up & Staffed 8	Health Maintenance	)		verage Beds Us		0	Bassine	ets	0

Beds Set Up & Staffed 225 Discharges Inpatient Days 411

Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

Yes Yes Average Beds Used Discharges Inpatient Days

Bassinets 0 **Total Births** 0 Newborn Days

0

0

# 329 Ascension Wisconsin Hospital - Greenfield

Milwaukee, WI 53220

,	Level of	Beds Set Up & Staffed	Discharges &	Patient Days	Occupancy	Average Census	Average Length of Stay	
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)	
General Medical-Surgical								
Adult Medical-Surgical, Acute	1	8	225	411	14.1%	1.1	1.8	
Orthopedic	5	0	0	0	0.0%	0.0	0.0	
Rehabilitation & Physical Medicine	5	0	0	0	0.0%	0.0	0.0	
Hospice	5	0	0	0	0.0%	0.0	0.0	
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0	
Other Acute	5	0	0	0	0.0%	0.0	0.0	
Pediatric, acute	5	0	0	0	0.0%	0.0	0.0	
Obstetrics	5	0	0	0	0.0%	0.0	0.0	
Psychiatric	5	0	0	0	0.0%	0.0	0.0	
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0	
ICU/CCU								
Medical-Surgical Intensive Care	5	0	0	0	0.0%	0.0	0.0	
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0	
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0	
Burn Care	5	0	0	0	0.0%	0.0	0.0	
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0	
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0	
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0	
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0	
Subacute care	5	0	0	0	0.0%	0.0	0.0	
Other inpatient	5	0	0	0	0.0%	0.0	0.0	

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	0	0	0.0	Surgical Personnel		0	0	0.0
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		3	1	3.3
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		0	0	0.0
Dental Hygienists	0	0	0.0	Occupational Therapists		0	0	0.0
Registered Nurses	9	6	10.2	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		0	0	0.0
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		0	0	0.0
Ancillary Nursing Personnel	0	0	0.0	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		3	2	3.0
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		4	1	5.1
Pharmacy Personnel	0	0	0.0					
Clinical Laboratory Personnel	4	4	4.5		Total	23	14	26.1

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

## 329 Ascension Wisconsin Hospital - Greenfield

329 Ascension Wisconsin Hosp	oital - Greenfield			ı	1		ı			
Milwaukee, WI 53220			All GMS Ho	spitals	Analysis Ar	ea	Volume G	roup	FY 2023	3 vs.
Oalastad Financi I Ot 11 11		EV 0000	,,,	Б."	2B	D-"	2	D "	<b>5</b> .	Б."
Selected Financial Statistics  Gross Revenue as % of Total	Cross Detiont Bayer	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY	Ratio
Medicare	\$12,198,369;	33.2%	48.2%	0.69	47.5%	0.70	47.8%	0.69	0.0%	N/A
		31.2%	14.2%							
Medical Assistance	\$11,486,244	23.9%		2.20	20.6%	1.51	12.9%	2.43	0.0%	N/A
Commercial All Other	\$8,780,656 \$4,344,760		32.4% 5.2%	0.74	29.1% 2.7%	0.82 4.27	35.2% 4.2%	0.68	0.0%	N/A
	\$4,311,769;	11.7%	3.2%	2.24	Z.170	4.21	4.2%	2.79	0.0%	N/A
Deductions as % of Total Gro Medicare	ss Patient Revenue \$0;	0.0%	37.1%	N/A	38.0%	N/A	28.9%	N/A	0.0%	N/A
Medicale Medical Assistance	\$0;	0.0%	11.2%				8.0%		0.0%	
				N/A	16.0%	N/A		N/A		N/A
Commercial	\$0	0.0%	14.9%	N/A	14.2%	N/A	13.7%	N/A	0.0%	N/A
Charity Care	\$72,282	0.2%	0.7%	0.27	1.0%	0.21	0.6%	0.35	0.0%	N/A
Bad Debt	\$32,855	0.1%	0.8%	0.11	0.8%	0.12	0.8%	0.11	0.0%	N/A
All Other	\$28,815,136	78.4%	3.1%	25.02	1.4%	55.17	5.2%	15.00	0.0%	N/A
Total Deductions	\$28,920,273	78.6%	67.9%	1.16	71.4%	1.10	57.3%	1.37	0.0%	N/A
Other Revenue & Net Gains o										
Other Revenue as % of Tota		0.0%	6.4%	N/A	9.2%	N/A	2.9%	N/A	0.0%	N/A
Net Gains/Losses as % of N		N/A	11.1%	N/A	N/A	N/A	7.9%	N/A	0.0%	N/A
Expenses as % of Total Expenses										
Salary/Fringe Benefits	\$3,416,144	38.9%	41.6%	0.94	33.3%	1.17	41.9%	0.93	0.0%	N/A
Supplies & Services	\$4,025,768	45.8%	52.7%	0.87	61.4%	0.75	51.7%	0.89	0.0%	N/A
Capital Component	\$1,338,895	15.2%	5.7%	2.65	5.3%	2.90	6.4%	2.38	0.0%	N/A
Fiscal Statistics										
Operating Margin (%)		-11.8%	6.4%	N/A	9.2%	N/A	12.9%	N/A	0.0%	N/A
Total Hospital Net Income (9	<b>%</b> )	-11.8%	7.1%	N/A	5.8%	N/A	13.9%	N/A	0.0%	N/A
Return on Equity (%)		-8.6%	3.1%	N/A	4.0%	N/A	1.2%	N/A	0.0%	N/A
Current Ratio		1.2	2.9	0.43	13.4	0.09	1.0	1.24	0.0	N/A
Days in Net Patient Account	s Receivable	63.6	85.9	0.74	55.9	1.14	442.3	0.14	0.0	N/A
Average Payment Period		77.9	125.5	0.62	25.4	3.07	1183.6	0.07	0.0	N/A
Equity Financing (%)		0.0%	57.8%	N/A	88.1%	N/A	33.2%	N/A	0.0%	N/A
Long-Term Debt to Equity R	atio	0.0	0.4	N/A	0.1	N/A	1.2	N/A	0.0	N/A
Times Interest Earned		0.0	12.0	N/A	9.8	N/A	46.5	N/A	0.0	N/A
Total Asset Turnover		0.7	0.4	1.72	0.7	1.02	0.1	8.78	0.0	N/A
Average Age of Plant (Years	(3	2.2	19.6	0.11	13.4	0.16	99.6	0.02	0.0	N/A
Increase (Decrease) Total N		14.4%	3.9%	3.65	2.3%	6.25	20.1%	0.72	0.0%	N/A
Outpatient Gross Revenue (		94.7%	67.6%	1.40	56.1%	1.69	85.5%	1.11	N/A	N/A
Net Revenue Statistics										
Inpatient Net Revenue per D	)ischarge	\$3,977	\$19,469	0.20	\$27,430	0.15	\$16,973	0.23	\$0	N/A
Inpatient Net Revenue per D	•	\$2,210	\$3,859	0.57	\$4,579	0.48	\$3,576	0.62	\$0	N/A
Outpatient Net Revenue per		\$730	\$875	0.83	\$907	0.81	\$948	0.77	<b>\$</b> 0	N/A
		;	•		φοσι	;			d Balances	14// (
Income State Gross Patient Revenue (GPR)	\$36,777,038	Cach & Ca	ısh Equivalents	ssets	\$0	Curro	ent Liabilities	illes & Full		1,861,889
` ,									φ	
Less Deductions	\$28,920,273	Net Patient Receivables		\$1,368,370		Term Debt		<b>646</b>	\$0 2022 102	
Net Patient Revenue	\$7,856,765	Other Receivables		\$7,033		Liabilities			2,833,183	
Plus Other Revenue	\$0 \$7,956,765	lond Dull	dingo 9 Equipmen	at (Nlat)	<b>0007</b> 450	Suc	ototal		\$12	1,695,072
Total Revenue	\$7,856,765		dings & Equipmer	ıı (Net)	\$287,458	1 1 1	Aniata d Frond D		<b>.</b>	0000040
Less Expenses	\$8,780,807	Other Asse	ะเร		\$9,035,568		stricted Fund Ba		-\$3	3,996,643
Non-Operating Gains/Losses	\$510	T-4.1.4			<b>#40.000.400</b>		icted Fund Bala		<b>*</b> 4.4	\$0
Net Income	-\$923,532	Total Asse	ıs		\$10,698,429	iotal	Liabilities & Fur	ia Balance	\$10	0,698,429

168 Aurora Sinai Medical Center

945 N 12th Street, PO Box 342

Milwaukee, WI 53233 414

Fiscal Year: 01/01 to 12/31 Type: GMS

General Medical & Surgical

County: Analysis Area: Milwaukee Milwaukee County (2B)

Volume Group:

14-219-2000 Contro	l: Other Not-For-Profit
--------------------	-------------------------

			All GMS Hospitals		Analysis Area 2B		Volume Group 6		FY 2023 v	s. 2022
Selected Utilization Statistics		FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)										
Adult Medical-Surgical		46.2%	61.5%	0.75	76.0%	0.61	62.5%	0.74	47.0%	0.98
Obstetrics		42.8%	41.1%	1.04	50.2%	0.38	35.5%	1.21	36.5%	1.17
Pediatrics		0.0%	67.0%	N/A	92.5%	N/A	90.3%	N/A	0.0%	N/A
Total Hospital		44.7%	61.6%	0.73	76.0%	0.59	61.3%	0.73	43.1%	1.04
Average Census (Patients)										
Adult Medical-Surgical		42.9	24.9	1.72	84.6	0.51	27.9	1.54	43.7	0.98
Obstetrics		19.3	5.0	3.85	19.6	0.98	4.2	4.60	18.6	1.03
Pediatrics		0.0	1.7	N/A	9.0	N/A	3.6	N/A	0.0	N/A
Total Hospital		97.0	44.9	2.16	130.7	0.74	54.3	1.79	96.1	1.01
Average Length of Stay (Days)										
Adult Medical-Surgical		5.6	4.5	1.23	5.4	1.03	4.4	1.27	6.5	0.86
Obstetrics		2.9	2.4	1.19	2.6	1.11	2.4	1.20	2.9	0.99
Pediatrics		0.0	3.8	N/A	3.4	N/A	3.4	N/A	0.0	N/A
Total Hospital		5.9	4.9	1.21	6.0	0.98	4.7	1.25	6.2	0.94
Surgical Operations										
Inpatient		1,393	989	1.41	2,630	0.53	1,120	1.24	1,297	1.07
Outpatient		2,494	4,208	0.59	5,126	0.49	5,321	0.47	2,736	0.91
Inpatient as % of All Surgeries		35.8%	19.0%	1.88	33.9%	1.06	17.4%	2.06	32.2%	1.11
Outpatient Visits										
Non-Emergency Visits		137,345	131,799	1.04	218,170	0.63	201,183	0.68	133,850	1.03
Emergency Visits		49,397	16,822	2.94	34,394	1.44	23,507	2.10	47,510	1.04
Full-Time Equivalents (FTEs)						0.75	10.1			
Administrators		32.0	17.5	1.83	42.7	0.75	18.1	1.76	30.0	1.07
Nurses, Licensed		522.7	232.9	2.24	550.7	0.95	312.2	1.67	493.3	1.06
Ancillary Nursing Personnel		148.9	42.6	3.49	120.2	1.24	44.9	3.32	147.6	1.01
All Other Personnel		1,159.1	453.0	2.56	947.6	1.22	592.5	1.96	1,119.5	1.04
Total FTEs		1,862.7	746.0	2.50	1,661.2	1.12	967.7	1.92	1,790.4	1.04
FTEs per 100 Patient Census (A	djusted)	45.0	40.0	4.00	44.4	4.40	0.7	4.00	40.0	4.44
Administrators		15.8	12.3	1.28	14.4	1.10	9.7	1.62	13.8	1.14
Nurses, Licensed		257.8	163.8	1.57	185.1	1.39	167.7	1.54	227.4	1.13
Ancillary Nursing Personnel		73.5	30.0	2.45	40.4	1.82	24.1	3.05	68.0	1.08
All Other Personnel		571.7	318.6	1.79	318.5	1.80	318.3	1.80	516.0	1.11
Total FTEs		918.8	524.6	1.75	558.3	1.65	519.9	1.77	825.3	1.11
Total Hospital:	0.47	Contract with:			care-certified S			Newborn		0.4
Beds Set Up & Staffed	217	Health Maintenance	yes		verage Beds Us	ed	0	Bassii		31
Discharges	3,014	Organization (HMC	)) 163	D	ischarges		0	Total I	3 Irths 2	,168

Yes

Beds Set Up & Discharges 6,014 Inpatient Days 35,398

Organization (HMO) Preferred Provider Organization (PPO)

Average Bed Discharges Inpatient Days 0 Total Births 2,168 0 Newborn Days 3,709

# 168 Aurora Sinai Medical Center

Milwaukee, WI 53233

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	93	2,794	15,674	46.2%	42.9	5.6
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	3	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	2	14	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	45	2,433	7,032	42.8%	19.3	2.9
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	22	674	4,841	60.3%	13.3	7.2
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	1	43	359	7,851	50.0%	21.5	21.9
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	4	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	32	0	32.0	Surgical Personnel	32	9	36.3
Physicians & Dentists	98	45	114.8	Radiological Services Personnel	36	21	44.5
Medical & Dental Residents	64	0	64.0	Respiratory Therapists	31	6	31.7
Dental Hygienists	0	0	0.0	Occupational Therapists	7	8	11.7
Registered Nurses	385	192	467.4	Occupational Therapy Assistants/Aides	0	0	0.0
Certified Nurse Midwives	10	5	11.8	Physical Therapists	16	11	20.1
Licensed Practical Nurses	1	2	1.6	Physical Therapy Assistants/Aides	6	6	7.4
Ancillary Nursing Personnel	91	124	148.9	Recreational Therapists	0	0	0.0
Physician Assistants	29	6	30.7	Dietitians & Nutritionists	10	6	12.9
Nurse Practitioners	18	5	21.0	Psychologists	4	0	4.0
Certified Registered Nurse Anesthetists	2	3	2.7	Social Workers	30	5	33.3
Clinical Nurse Specialists	12	12	18.2	All Other Health Professionals	156	58	178.6
Health Info Mgmt-Administrators/Technicians	26	3	27.3	All Other Personnel	327	73	353.5
Pharmacy Personnel	87	23	94.5				
Clinical Laboratory Personnel	29	12	36.0		Total 1,590	657	1,862.7

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 168 Aurora Sinai Medical Center

Selected Financial Statistics	
Medicare         \$308,312,392;         31,9%         48,2%         0.66         47,5%         0.67         44,9%         0.71         32,0%           Medical Assistance         \$44,027,554;         45,6%         14,2%         3,21         0.68         2,21         18,0%         2,54         47,0%           Commercial         \$181,404,521;         18,8%         32,4%         0.58         29,1%         0.65         32,5%         0.58         17,9%           All Other         \$35,09,614;         3.7%         5.2%         0.70         2.7%         1,33         4.6%         0.80         32,5%           Deductions as % of Total Gross Patient Revenue         \$253,678,025;         27,3%         37,1%         0.74         38,0%         0.72         35,8%         0.76         27.0%           Medical Assistance         \$365,280,301;         37,8%         11,2%         3.8         16,0%         0.27         14,0%         0.72         35,8%         0.76         27.0%           Charity Care         \$12,666,555;         1,3%         0.74         1,0%         1,1         0.61         14,2%         0.64         1,2,9%         0.66         7,8%           Bad Debt         \$9,472,201;         1,0%         0.8% </td <td>Ratio</td>	Ratio
Medical Assistance   \$440,527,554   45.6%   14.2%   3.21   20.6%   2.21   18.0%   2.54   47.0%   Commercial   \$181,404,527   18.8%   32.4%   0.58   29.1%   0.65   32.5%   0.58   17.9%   All Other   \$35,309,614   3.7%   5.2%   0.70   2.7%   1.33   4.6%   0.80   3.2%   Doductions as % of Total Gross Patient Revenue   \$263,678,025   27.3%   37.1%   0.74   38.0%   0.72   35.8%   0.76   27.0%   Medical Assistance   \$365,280,301   37.8%   11.2%   33.88   16.0%   2.37   14.0%   2.70   39.4%   Commercial   \$88,226,202   9.1%   14.9%   0.61   14.2%   0.64   13.9%   0.66   7.8%   Charity Care   \$12,666,555   1.3%   0.7%   1.80   1.0%   1.38   0.5%   2.46   1.4%   All Other   \$13,203,980   1.4%   33.1%   0.44   1.4%   0.96   2.9%   0.47   1.0%   Total Deductions   \$752,527,264   77.9%   67.9%   1.15   71.4%   1.09   67.9%   1.15   77.4%   Other Revenue as % of Total Revenue   5.7%   6.4%   0.90   9.2%   0.66   6.1%   0.94   4.6%   Supplies & Services   \$113,235,073   46.7%   41.6%   1.12   33.3%   1.40   43.9%   1.06   45.5%   Supplies & Services   \$117,604,104   48.5%   52.7%   0.92   61.4%   0.79   49.1%   0.99   4.8%   Fiscal Statistics   Operating Margin (%)   -7.3%   6.4%   NIA	
Commercial   \$181,404,521   18.8%   32.4%   0.58   29.1%   0.65   32.5%   0.58   17.9%	1.00
All Other	0.97
Deductions as % of Total Gross Patient Revenue	1.05
Medicare         \$263,678,025;         27.3%         37.1%         0.74         38.0%         0.72         35.8%         0.76         27.0%           Medical Assistance         \$365,280,3011         37.8%         11.2%         3.38         16.0%         2.37         14.0%         2.70         39.4%           Commercial         \$88,226,202;         9.1%         14.9%         0.61         14.2%         0.64         13.9%         0.66         7.8%           Charity Care         \$12,666,555;         1.3%         0.7%         1.80         1.0%         1.38         0.5%         2.46         1.4%           Bad Debt         \$9,472,201;         1.0%         0.8%         1.16         0.8%         1.29         0.8%         1.18         0.5%         2.46         1.4%           All Other         \$13,203,980;         1.4%         3.1%         0.44         1.4%         0.96         2.9%         0.47         1.0%           Other Revenue as % of Total Revenue         5.7%         6.4%         0.90         9.2%         0.62         6.1%         0.94         4.6%           Net Gains/Losses as % of Total Expenses         Salarylines & Services         \$111,2325,073         46.7%         41.6%         1.12 <t< td=""><td>1.16</td></t<>	1.16
Medical Assistance	
Commercial   \$88,26,202   9,1%   14,9%   0,61   14,2%   0,64   13,9%   0,66   7,8%   Charity Care   \$12,666,555   1,3%   0,7%   1,80   1,0%   1,38   0,5%   2,46   1,4%   Ead Debt   \$9,472,201   1,0%   0,8%   1,16   0,8%   1,29   0,8%   1,18   0,8%   All Other   \$13,203,980   1,4%   3,1%   0,44   1,4%   0,96   2,9%   0,47   1,0%   1,0%   1,15   71,4%   1,09   67,9%   1,15   77,4%   1,09   1,15   77,4%   1,09   1,15   77,4%   1,09   1,15   77,4%   1,09   1,15   77,4%   1,09   1,15   77,4%   1,09   1,15   77,4%   1,09   1,15   77,4%   1,09   1,15   77,4%   1,09   1,15   71,45   1,15   1	1.01
Charity Care	0.96
Bad Debt \$9,472,201 1.0% 0.8% 1.16 0.8% 1.29 0.8% 1.18 0.8% All Other \$13,203,980 1.4% 3.1% 0.44 1.4% 0.96 2.9% 0.47 1.0% Total Deductions \$752,527,264; 77.9% 67.9% 1.15 77.4% 1.09 67.9% 1.00 6.1% 0.94 4.6% 1.12 8.10 6.1% 0.94 4.6% 1.12 8.10 6.1% 0.99 4.1% 0.2% 1.06 45.5% 1.	1.17
Bad Debt \$9,472,201 1.0% 0.8% 1.16 0.8% 1.29 0.8% 1.18 0.8% All Other \$13,203,980 1.4% 3.1% 0.44 1.4% 0.96 2.9% 0.47 1.0% Total Deductions \$752,527,264; 77.9% 67.9% 1.15 77.4% 1.09 67.9% 1.00 6.14 6.0% 1.12 8.00 6.1% 1.00 6.14 6.0% 1.12 8.00 6.1% 1.00 6.14 6.0% 1.00 6.14 6.0% 1.12 8.00 6.1% 1.00 6.14 6.0% 1.00 6.14	0.95
All Other   \$13,203,980   1.4%   3.1%   0.44   1.4%   0.96   2.9%   0.47   1.0%   Total Deductions   \$752,527,264   77.9%   67.9%   1.15   71.4%   1.09   67.9%   1.15   77.4%   77.	1.18
Total Deductions   \$752,527,264   77.9%   67.9%   1.15   71.4%   1.09   67.9%   1.15   77.4%	1.35
Other Revenue & Net Gains or Losses         Other Revenue as % of Total Revenue         5.7%         6.4%         0.90         9.2%         0.62         6.1%         0.94         4.6%           Net Gains/Losses as % of Not Income         N/A         11.1%         N/A         N/A         N/A         10.0%         N/A         0.2%           Expenses as % of Total Expenses         Salary/Fringe Benefits         \$113,235,073;         46.7%         41.6%         1.12         33.3%         1.40         43.9%         1.06         45.5%           Supplies & Services         \$117,604,104;         48.5%         52.7%         0.92         61.4%         0.79         49.1%         0.99         49.7%           Capital Component         \$11,613,682;         4.8%         5.7%         0.83         5.3%         0.91         6.9%         0.69         4.8%           Fiscal Statistics           Operating Margin (%)         -7.3%         6.4%         N/A         9.2%         N/A         7.1%         N/A         11.9%           Return on Equity (%)         -3.6%         3.1%         N/A         4.0%         N/A         7.8%         N/A         11.9%         0.4         -1.9%           Current Ratio         23.7         2.	1.01
Other Revenue as % of Total Revenue         5.7%         6.4%         0.90         9.2%         0.62         6.1%         0.94         4.6%           Net Gains/Losses as % of Total Expenses         N/A         11.1%         N/A         N/A         N/A         10.0%         N/A         0.2%           Expenses as % of Total Expenses         \$113,235,073         46.7%         41.6%         1.12         33.3%         1.40         43.9%         1.06         45.5%           Supplies & Services         \$117,604,104         48.5%         52.7%         0.92         61.4%         0.79         49.1%         0.99         49.7%           Capital Component         \$11,613,682         4.8%         5.7%         0.83         5.3%         0.91         6.9%         0.69         4.8%           Fiscal Statistics           Operating Margin (%)         -7.3%         6.4%         N/A         9.2%         N/A         7.1%         N/A         -11.9%           Total Hospital Net Income (%)         -7.2%         6.4%         N/A         9.2%         N/A         7.1%         N/A         -11.9%           Return on Equity (%)         -3.6%         3.1%         N/A         4.0%         N/A         7.1%         N/A	
Net Gains/Losses as % of Net Income   N/A   11.1%   N/A   N/A   N/A   N/A   10.0%   N/A   0.2%	1.25
Expenses as % of Total Expenses   Salary/Fringe Benefits   \$113,235,073   46.7%   41.6%   1.12   33.3%   1.40   43.9%   1.06   45.5%   Supplies & Services   \$117,604,104   48.5%   52.7%   0.92   61.4%   0.79   49.1%   0.99   49.7%   Capital Component   \$11,613,682   4.8%   5.7%   0.83   5.3%   0.91   6.9%   0.69   4.8%   Escal Statistics   Operating Margin (%)   -7.3%   6.4%   N/A   9.2%   N/A   7.1%   N/A   -11.9%   N/A   Total Hospital Net Income (%)   -7.2%   7.1%   N/A   5.8%   N/A   7.8%   N/A   -11.9%   N/A   Current Ratio   23.7   2.9   8.25   13.4   1.76   2.2   10.74   27.5   Days in Net Patient Accounts Receivable   65.1   85.9   0.76   55.9   1.16   119.9   0.54   67.1   Average Payment Period   26.8   125.5   0.21   25.4   1.05   229.7   0.12   22.6   Equity Financing (%)   96.2%   57.8%   1.67   88.1%   1.09   53.3%   1.81   91.7%   Long-Term Debt to Equity Ratio   0.0   0.4   N/A   0.1   N/A   0.5   N/A   0.0   Times Interest Earned   -8.0   12.0   N/A   9.8   N/A   9.1   N/A   -17.2   Total Asset Turnover   0.5   0.4   1.15   0.7   0.68   0.3   1.84   0.5   Average Age of Plant (Years)   11.3   19.6   0.58   13.4   0.84   25.3   0.45   11.0   Increase (Decrease) Total Net Patient Revenue   5.6%   3.9%   1.42   2.3%   2.43   4.1%   1.37   -2.8%   Outpatient Gross Revenue (% of Total GPR)   61.2%   67.6%   0.91   56.1%   1.09   71.5%   0.86   61.3%   Net Revenue per Discharge   \$17,445   \$19,469   0.90   \$27,430   0.64   \$18,306   0.95   \$14,561   Inpatient Net Revenue per Day   \$3.653   \$3.859   0.95   \$4,579   0.80   \$3.976   0.92   \$2.666   \$3.9%   0.95   \$4,579   0.80   \$3.976   0.92   \$2.666   \$3.9%   0.95   \$4,579   0.80   \$3.976   0.92   \$2.666   \$3.9%   0.95   \$4,579   0.80   \$3.976   0.92   \$2.666   \$3.9%   0.95   \$4,579   0.80   \$3.976   0.92   \$2.666   \$3.9%   0.95   \$4,579   0.80   \$3.976   0.92   \$2.666   \$3.9%   0.95   \$4,579   0.80   \$3.976   0.92   \$2.666   \$3.9%   0.95   \$4,579   0.80   \$3.976   0.92   \$2.666   \$3.9%   0.95   \$3.859   0.95   \$4,579   0.80   \$3.976   0.92   \$2.666	N/A
Salary/Fringe Benefits         \$113,235,073         46.7%         41.6%         1.12         33.3%         1.40         43.9%         1.06         45.5%           Supplies & Services         \$117,604,104         48.5%         52.7%         0.92         61.4%         0.79         49.1%         0.99         49.7%           Capital Component         \$11,613,682         4.8%         5.7%         0.83         5.3%         0.91         6.9%         0.69         48.7%           Fiscal Statistics         Operating Margin (%)         -7.3%         6.4%         N/A         9.2%         N/A         7.1%         N/A         -11.9%           Total Hospital Net Income (%)         -7.2%         7.1%         N/A         5.8%         N/A         7.1%         N/A         -11.9%           Return on Equity (%)         -3.6%         3.1%         N/A         4.0%         N/A         2.1%         N/A         -5.7%           Current Ratio         23.7         2.9         8.25         13.4         1.76         2.2         10.74         27.5           Days in Net Patient Accounts Receivable         65.1         85.9         0.76         55.9         1.16         119.9         0.54         67.1	
Supplies & Services         \$117,604,104         48.5%         52.7%         0.92         61.4%         0.79         49.1%         0.99         49.7%           Capital Component         \$11,613,682         4.8%         5.7%         0.83         5.3%         0.91         6.9%         0.69         4.8%           Fiscal Statistics           Operating Margin (%)         -7.3%         6.4%         N/A         9.2%         N/A         7.1%         N/A         -11.9%           Total Hospital Net Income (%)         -7.2%         7.1%         N/A         5.8%         N/A         7.1%         N/A         -11.9%           Return on Equity (%)         -3.6%         3.1%         N/A         4.0%         N/A         2.1%         N/A         -5.7%           Current Ratio         23.7         2.9         8.25         13.4         1.76         2.2         10.74         27.5           Days in Net Patient Accounts Receivable         65.1         85.9         0.76         55.9         1.16         119.9         0.54         67.1           Average Payment Period         26.8         125.5         0.21         25.4         1.05         229.7         0.12         22.6           Equity Fi	1.03
Capital Component         \$11,613,682         4.8%         5.7%         0.83         5.3%         0.91         6.9%         0.69         4.8%           Fiscal Statistics           Operating Margin (%)         -7.3%         6.4%         N/A         9.2%         N/A         7.1%         N/A         -11.9%           Total Hospital Net Income (%)         -7.2%         7.1%         N/A         5.8%         N/A         7.8%         N/A         -11.9%           Return on Equity (%)         -3.6%         3.1%         N/A         4.0%         N/A         2.1%         N/A         -5.7%           Current Ratio         23.7         2.9         8.25         13.4         1.76         2.2         10.74         27.5           Days in Net Patient Accounts Receivable         65.1         85.9         0.76         55.9         1.16         119.9         0.54         67.1           Average Payment Period         26.8         125.5         0.21         25.4         1.05         229.7         0.12         22.6           Equity Financing (%)         96.2%         57.8%         1.67         88.1%         1.09         53.3%         1.81         91.7%           Long-Term Debt to Equity Ratio	0.98
Piscal Statistics   Operating Margin (%)	1.00
Operating Margin (%)         -7.3%         6.4%         N/A         9.2%         N/A         7.1%         N/A         -11.9%           Total Hospital Net Income (%)         -7.2%         7.1%         N/A         5.8%         N/A         7.8%         N/A         -11.9%           Return on Equity (%)         -3.6%         3.1%         N/A         4.0%         N/A         2.1%         N/A         -5.7%           Current Ratio         23.7         2.9         8.25         13.4         1.76         2.2         10.74         27.5           Days in Net Patient Accounts Receivable         65.1         85.9         0.76         55.9         1.16         119.9         0.54         67.1           Average Payment Period         26.8         125.5         0.21         25.4         1.05         229.7         0.12         22.6           Equity Financing (%)         96.2%         57.8%         1.67         88.1%         1.09         53.3%         1.81         91.7%           Long-Term Debt to Equity Ratio         0.0         0.4         N/A         0.1         N/A         0.5         N/A         9.1         N/A         9.1         N/A         9.1         N/A         9.1         N/A	
Total Hospital Net Income (%) Return on Equity (%)	0.61
Return on Equity (%)         -3.6%         3.1%         N/A         4.0%         N/A         2.1%         N/A         -5.7%           Current Ratio         23.7         2.9         8.25         13.4         1.76         2.2         10.74         27.5           Days in Net Patient Accounts Receivable         65.1         85.9         0.76         55.9         1.16         119.9         0.54         67.1           Average Payment Period         26.8         125.5         0.21         25.4         1.05         229.7         0.12         22.6           Equity Financing (%)         96.2%         57.8%         1.67         88.1%         1.09         53.3%         1.81         91.7%           Long-Term Debt to Equity Ratio         0.0         0.4         N/A         0.1         N/A         0.5         N/A         0.0           Times Interest Earned         -8.0         12.0         N/A         9.8         N/A         9.1         N/A         -17.2           Total Asset Turnover         0.5         0.4         1.15         0.7         0.68         0.3         1.84         0.5           Average Age of Plant (Years)         11.3         19.6         0.58         13.4         0.84	0.61
Current Ratio         23.7         2.9         8.25         13.4         1.76         2.2         10.74         27.5           Days in Net Patient Accounts Receivable         65.1         85.9         0.76         55.9         1.16         119.9         0.54         67.1           Average Payment Period         26.8         125.5         0.21         25.4         1.05         229.7         0.12         22.6           Equity Financing (%)         96.2%         57.8%         1.67         88.1%         1.09         53.3%         1.81         91.7%           Long-Term Debt to Equity Ratio         0.0         0.4         N/A         0.1         N/A         0.5         N/A         0.0           Times Interest Earned         -8.0         12.0         N/A         9.8         N/A         9.1         N/A         0.0           Total Asset Turnover         0.5         0.4         1.15         0.7         0.68         0.3         1.84         0.5           Average Age of Plant (Years)         11.3         19.6         0.58         13.4         0.84         25.3         0.45         11.0           Increase (Decrease) Total Net Patient Revenue         5.6%         3.9%         1.42         2.3%	0.63
Days in Net Patient Accounts Receivable         65.1         85.9         0.76         55.9         1.16         119.9         0.54         67.1           Average Payment Period         26.8         125.5         0.21         25.4         1.05         229.7         0.12         22.6           Equity Financing (%)         96.2%         57.8%         1.67         88.1%         1.09         53.3%         1.81         91.7%           Long-Term Debt to Equity Ratio         0.0         0.4         N/A         0.1         N/A         0.5         N/A         0.0           Times Interest Earned         -8.0         12.0         N/A         9.8         N/A         9.1         N/A         0.0           Total Asset Turnover         0.5         0.4         1.15         0.7         0.68         0.3         1.84         0.5           Average Age of Plant (Years)         11.3         19.6         0.58         13.4         0.84         25.3         0.45         11.0           Increase (Decrease) Total Net Patient Revenue         5.6%         3.9%         1.42         2.3%         2.43         4.1%         1.37         -2.8%           Outpatient Gross Revenue (% of Total GPR)         61.2%         67.6% <td< td=""><td>0.86</td></td<>	0.86
Average Payment Period       26.8       125.5       0.21       25.4       1.05       229.7       0.12       22.6         Equity Financing (%)       96.2%       57.8%       1.67       88.1%       1.09       53.3%       1.81       91.7%         Long-Term Debt to Equity Ratio       0.0       0.4       N/A       0.1       N/A       0.5       N/A       0.0         Times Interest Earned       -8.0       12.0       N/A       9.8       N/A       9.1       N/A       -17.2         Total Asset Turnover       0.5       0.4       1.15       0.7       0.68       0.3       1.84       0.5         Average Age of Plant (Years)       11.3       19.6       0.58       13.4       0.84       25.3       0.45       11.0         Increase (Decrease) Total Net Patient Revenue       5.6%       3.9%       1.42       2.3%       2.43       4.1%       1.37       -2.8%         Outpatient Gross Revenue (% of Total GPR)       61.2%       67.6%       0.91       56.1%       1.09       71.5%       0.86       61.3%         Net Revenue Statistics         Inpatient Net Revenue per Discharge       \$17,445       \$19,469       0.90       \$27,430       0.64       \$18	0.97
Equity Financing (%)         96.2%         57.8%         1.67         88.1%         1.09         53.3%         1.81         91.7%           Long-Term Debt to Equity Ratio         0.0         0.4         N/A         0.1         N/A         0.5         N/A         0.0           Times Interest Earned         -8.0         12.0         N/A         9.8         N/A         9.1         N/A         -17.2           Total Asset Turnover         0.5         0.4         1.15         0.7         0.68         0.3         1.84         0.5           Average Age of Plant (Years)         11.3         19.6         0.58         13.4         0.84         25.3         0.45         11.0           Increase (Decrease) Total Net Patient Revenue         5.6%         3.9%         1.42         2.3%         2.43         4.1%         1.37         -2.8%           Outpatient Gross Revenue (% of Total GPR)         61.2%         67.6%         0.91         56.1%         1.09         71.5%         0.86         61.3%           Net Revenue Statistics         Inpatient Net Revenue per Discharge         \$17,445         \$19,469         0.90         \$27,430         0.64         \$18,306         0.95         \$14,561           Inpatient Net Revenue per Day<	1.18
Long-Term Debt to Equity Ratio         0.0         0.4         N/A         0.1         N/A         0.5         N/A         0.0           Times Interest Earned         -8.0         12.0         N/A         9.8         N/A         9.1         N/A         -17.2           Total Asset Turnover         0.5         0.4         1.15         0.7         0.68         0.3         1.84         0.5           Average Age of Plant (Years)         11.3         19.6         0.58         13.4         0.84         25.3         0.45         11.0           Increase (Decrease) Total Net Patient Revenue         5.6%         3.9%         1.42         2.3%         2.43         4.1%         1.37         -2.8%           Outpatient Gross Revenue (% of Total GPR)         61.2%         67.6%         0.91         56.1%         1.09         71.5%         0.86         61.3%           Net Revenue Statistics         Inpatient Net Revenue per Discharge         \$17,445         \$19,469         0.90         \$27,430         0.64         \$18,306         0.95         \$14,561           Inpatient Net Revenue per Day         \$3,653         \$3,859         0.95         \$4,579         0.80         \$3,976         0.92         \$2,666	1.05
Times Interest Earned         -8.0         12.0         N/A         9.8         N/A         9.1         N/A         -17.2           Total Asset Turnover         0.5         0.4         1.15         0.7         0.68         0.3         1.84         0.5           Average Age of Plant (Years)         11.3         19.6         0.58         13.4         0.84         25.3         0.45         11.0           Increase (Decrease) Total Net Patient Revenue         5.6%         3.9%         1.42         2.3%         2.43         4.1%         1.37         -2.8%           Outpatient Gross Revenue (% of Total GPR)         61.2%         67.6%         0.91         56.1%         1.09         71.5%         0.86         61.3%           Net Revenue Statistics         Inpatient Net Revenue per Discharge         \$17,445         \$19,469         0.90         \$27,430         0.64         \$18,306         0.95         \$14,561           Inpatient Net Revenue per Day         \$3,653         \$3,859         0.95         \$4,579         0.80         \$3,976         0.92         \$2,666	N/A
Total Asset Turnover         0.5         0.4         1.15         0.7         0.68         0.3         1.84         0.5           Average Age of Plant (Years)         11.3         19.6         0.58         13.4         0.84         25.3         0.45         11.0           Increase (Decrease) Total Net Patient Revenue         5.6%         3.9%         1.42         2.3%         2.43         4.1%         1.37         -2.8%           Outpatient Gross Revenue (% of Total GPR)         61.2%         67.6%         0.91         56.1%         1.09         71.5%         0.86         61.3%           Net Revenue Statistics         Inpatient Net Revenue per Discharge         \$17,445         \$19,469         0.90         \$27,430         0.64         \$18,306         0.95         \$14,561           Inpatient Net Revenue per Day         \$3,653         \$3,859         0.95         \$4,579         0.80         \$3,976         0.92         \$2,666	0.47
Average Age of Plant (Years)       11.3       19.6       0.58       13.4       0.84       25.3       0.45       11.0         Increase (Decrease) Total Net Patient Revenue       5.6%       3.9%       1.42       2.3%       2.43       4.1%       1.37       -2.8%         Outpatient Gross Revenue (% of Total GPR)       61.2%       67.6%       0.91       56.1%       1.09       71.5%       0.86       61.3%         Net Revenue Statistics       Inpatient Net Revenue per Discharge       \$17,445       \$19,469       0.90       \$27,430       0.64       \$18,306       0.95       \$14,561         Inpatient Net Revenue per Day       \$3,653       \$3,859       0.95       \$4,579       0.80       \$3,976       0.92       \$2,666	1.03
Increase (Decrease) Total Net Patient Revenue         5.6%         3.9%         1.42         2.3%         2.43         4.1%         1.37         -2.8%           Outpatient Gross Revenue (% of Total GPR)         61.2%         67.6%         0.91         56.1%         1.09         71.5%         0.86         61.3%           Net Revenue Statistics           Inpatient Net Revenue per Discharge         \$17,445         \$19,469         0.90         \$27,430         0.64         \$18,306         0.95         \$14,561           Inpatient Net Revenue per Day         \$3,653         \$3,859         0.95         \$4,579         0.80         \$3,976         0.92         \$2,666	1.03
Outpatient Gross Revenue (% of Total GPR)     61.2%     67.6%     0.91     56.1%     1.09     71.5%     0.86     61.3%       Net Revenue Statistics     Inpatient Net Revenue per Discharge     \$17,445     \$19,469     0.90     \$27,430     0.64     \$18,306     0.95     \$14,561       Inpatient Net Revenue per Day     \$3,653     \$3,859     0.95     \$4,579     0.80     \$3,976     0.92     \$2,666	N/A
Net Revenue Statistics         \$19,469         0.90         \$27,430         0.64         \$18,306         0.95         \$14,561           Inpatient Net Revenue per Day         \$3,653         \$3,859         0.95         \$4,579         0.80         \$3,976         0.92         \$2,666	1.00
Inpatient Net Revenue per Discharge       \$17,445       \$19,469       0.90       \$27,430       0.64       \$18,306       0.95       \$14,561         Inpatient Net Revenue per Day       \$3,653       \$3,859       0.95       \$4,579       0.80       \$3,976       0.92       \$2,666	1.00
Inpatient Net Revenue per Day \$3,653 \$3,859 0.95 \$4,579 0.80 \$3,976 0.92 \$2,666	1.20
	1.37
Outpatient Net Revenue per Visit \$630 \$875 0.72 \$907 0.69 \$752 0.84 \$703	0.90
	0.30
Income Statement Assets Liabilities & Fund Balances	444.040
	',114,019
Less Deductions \$752,527,264 Net Patient Receivables \$37,968,055 Long-Term Debt	\$0 \$220 FGG
	\$220,566
	,334,585
Total Revenue \$225,999,734 Land, Buildings & Equipment (Net) \$53,888,929	FF7 000
	,557,809
Non-Operating Gains/Losses \$125,000 : Restricted Fund Balance	\$0
Net Income -\$16,328,125 Total Assets \$459,892,393 Total Liabilities & Fund Balance \$459	,892,394

# 087 Aurora St Luke's Medical Center

2900 W Oklahoma Avenue Milwaukee, WI 53215 414-649-6000

Fiscal Year: Type:

01/01 to 12/31 GMS

General Medical & Surgical

County: Milwaukee Analysis Area:

Milwaukee County (2B)

Volume Group:

Control:	Other Not-For-Profit
----------	----------------------

			All GMS Ho	ospitals	Analysis Area 2B		Volume Group 7		FY 2023 vs	s. 2022
Selected Utilization Statistics		FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)										
Adult Medical-Surgical		77.1%	61.5%	1.25	76.0%	1.01	75.8%	1.02	74.7%	1.03
Obstetrics		0.0%	41.1%	N/A	50.2%	N/A	51.5%	N/A	0.0%	N/A
Pediatrics		0.0%	67.0%	N/A	92.5%	N/A	55.6%	N/A	0.0%	N/A
Total Hospital		77.8%	61.6%	1.26	76.0%	1.02	70.4%	1.11	77.3%	1.01
Average Census (Patients)										
Adult Medical-Surgical		319.1	24.9	12.80	84.6	3.77	100.5	3.18	314.6	1.01
Obstetrics		0.0	5.0	N/A	19.6	N/A	13.4	N/A	0.0	N/A
Pediatrics		0.0	1.7	N/A	9.0	N/A	4.8	N/A	0.0	N/A
Total Hospital		492.6	44.9	10.97	130.7	3.77	190.9	2.58	489.0	1.01
Average Length of Stay (Day	ys)									
Adult Medical-Surgical		5.9	4.5	1.30	5.4	1.09	4.8	1.22	6.7	0.89
Obstetrics		0.0	2.4	N/A	2.6	N/A	2.5	N/A	0.0	N/A
Pediatrics		0.0	3.8	N/A	3.4	N/A	4.2	N/A	0.0	N/A
Total Hospital		7.0	4.9	1.45	6.0	1.17	5.2	1.36	7.7	0.91
Surgical Operations										
Inpatient		8,521	989	8.62	2,630	3.24	3,644	2.34	8,021	1.06
Outpatient		11,508	4,208	2.73	5,126	2.25	11,922	0.97	11,628	0.99
Inpatient as % of All Surge	ries	42.5%	19.0%	2.24	33.9%	1.25	23.4%	1.82	40.8%	1.04
Outpatient Visits						0.05	110.001			
Non-Emergency Visits		446,389	131,799	3.39	218,170	2.05	419,931	1.06	444,068	1.01
Emergency Visits		68,694	16,822	4.08	34,394	2.00	42,605	1.61	65,656	1.05
Full-Time Equivalents (FTEs	s)				40.7	4.04	50.4			
Administrators		53.0	17.5	3.03	42.7	1.24	59.1	0.90	50.0	1.06
Nurses, Licensed	_	1,984.8	232.9	8.52	550.7	3.60	886.0	2.24	1,821.8	1.09
Ancillary Nursing Personne	el	652.2	42.6	15.30	120.2	5.43	175.9	3.71	557.1	1.17
All Other Personnel		3,573.4	453.0	7.89	947.6	3.77	1,728.4	2.07	3,420.2	1.04
Total FTEs		6,263.4	746.0	8.40	1,661.2	3.77	2,849.5	2.20	5,849.1	1.07
FTEs per 100 Patient Censu	s (Adjusted)	5.0	40.0	0.40	44.4	0.24	44.0	0.44	4.0	4.00
Administrators		5.0	12.3	0.40	14.4	0.34	11.2	0.44	4.6	1.08
Nurses, Licensed	-1	185.4	163.8	1.13	185.1	1.00	167.8	1.10	166.7	1.11
Ancillary Nursing Personne	eı	60.9	30.0	2.03	40.4	1.51	33.3	1.83	51.0	1.20
All Other Personnel		333.8	318.6	1.05	318.5	1.05 1.05	327.4	1.02 1.08	313.0	1.07
Total FTEs		585.1	524.6	1.12	558.3		539.8		535.3	1.09
Total Hospital:	000	Contract with:			care-certified Sv				Nursery:	0
Beds Set Up & Staffed	633	Health Maintenance	Yes		verage Beds Us	ea	0	Bassi		0
Discharges	25,533	Organization (HMC	)) .55	ט	ischarges		0	Total I	Birtns	0

Yes

Discharges 25,533 Inpatient Days 179,798

Organization (HMO) Preferred Provider Organization (PPO)

Discharges Inpatient Days

Total Births 0 0 0 Newborn Days 0

# 087 Aurora St Luke's Medical Center

Milwaukee, WI 53215

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	414	19,681	116,466	77.1%	319.1	5.9
Orthopedic	1	48	2,015	12,818	73.2%	35.1	6.4
Rehabilitation & Physical Medicine	1	45	1,108	13,857	84.4%	38.0	12.5
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	2	0	0	0	0.0%	0.0	0.0
Other Acute	2	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	2	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	1	45	962	13,453	81.9%	36.9	14.0
Cardiac Intensive Unit	1	54	1,172	15,555	78.9%	42.6	13.3
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	1	27	902	7,649	77.6%	21.0	8.5
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	e Part-Time	FTE
Administrators/Assistant Administrators	53	0	53.0	Surgical Personnel	165	31	179.1
Physicians & Dentists	330	43	349.6	Radiological Services Personnel	244	113	299.3
Medical & Dental Residents	121	0	121.0	Respiratory Therapists	46	28	54.9
Dental Hygienists	0	0	0.0	Occupational Therapists	35	21	46.2
Registered Nurses	1,463	512	1,717.8	Occupational Therapy Assistants/Aides	5	6	9.5
Certified Nurse Midwives	0	0	0.0	Physical Therapists	42	27	57.2
Licensed Practical Nurses	17	17	26.9	Physical Therapy Assistants/Aides	23	20	30.2
Ancillary Nursing Personnel	390	568	652.2	Recreational Therapists	1	2	2.1
Physician Assistants	67	11	72.3	Dietitians & Nutritionists	16	2	17.4
Nurse Practitioners	156	33	172.2	Psychologists	9	1	9.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers	32	15	39.5
Clinical Nurse Specialists	59	19	67.8	All Other Health Professionals	477	164	538.0
Health Info Mgmt-Administrators/Technicians	190	36	206.3	All Other Personnel	836	296	968.3
Pharmacy Personnel	220	84	256.3				
Clinical Laboratory Personnel	137	70	170.8		Total 5,266	2,153	6,263.4

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 087 Aurora St Luke's Medical Center

Milwaukee, WI 53215			All GMS Hos	spitals	Analysis Are	ea	Volume G	roup	FY 2023 vs. 2022	
Selected Financial Statistics		FY 2023	Value	Ratio	2B Value	Ratio	/ Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total Gross	s Patient Revenue									
Medicare	\$3,859,360,456	59.4%	48.2%	1.23	47.5%	1.25	48.7%	1.22	58.5%	1.01
Medical Assistance	\$905,100,776	13.9%	14.2%	0.98	20.6%	0.67	13.0%	1.07	14.0%	0.99
Commercial	\$1,552,709,268	23.9%	32.4%	0.74	29.1%	0.82	32.4%	0.74	24.9%	0.96
All Other	\$183,678,525	2.8%	5.2%	0.54	2.7%	1.03	5.9%	0.48	2.5%	1.12
Deductions as % of Total Gross Pa	tient Revenue									
Medicare	\$3,156,630,241	48.6%	37.1%	1.31	38.0%	1.28	38.0%	1.28	48.8%	1.00
Medical Assistance	\$759,157,574	11.7%	11.2%	1.04	16.0%	0.73	10.4%	1.12	11.9%	0.99
Commercial	\$833,714,318	12.8%	14.9%	0.86	14.2%	0.90	15.8%	0.81	13.1%	0.98
Charity Care	\$87,797,254	1.4%	0.7%	1.85	1.0%	1.42	0.8%	1.68	1.2%	1.15
Bad Debt	\$27,404,170	0.4%	0.8%	0.50	0.8%	0.55	0.8%	0.54	0.5%	0.91
All Other	\$67,011,876	1.0%	3.1%	0.33	1.4%	0.73	3.4%	0.31	1.0%	0.99
Total Deductions	\$4,931,715,433	75.9%	67.9%	1.12	71.4%	1.06	69.2%	1.10	76.4%	0.99
Other Revenue & Net Gains or Los	ses									
Other Revenue as % of Total Rev	renue	10.8%	6.4%	1.69	9.2%	1.17	7.4%	1.47	8.7%	1.24
Net Gains/Losses as % of Net Inc	come	0.1%	11.1%	0.01	N/A	N/A	7.6%	0.01	0.0%	2.07
Expenses as % of Total Expenses										
Salary/Fringe Benefits	\$464,747,621	31.5%	41.6%	0.76	33.3%	0.95	40.0%	0.79	33.3%	0.95
Supplies & Services	\$956,404,221	64.9%	52.7%	1.23	61.4%	1.06	54.9%	1.18	62.9%	1.03
Capital Component	\$52,018,964	3.5%	5.7%	0.61	5.3%	0.67	5.1%	0.69	3.7%	0.94
Fiscal Statistics										
Operating Margin (%)		16.2%	6.4%	2.55	9.2%	1.77	5.8%	2.79	11.3%	1.44
Total Hospital Net Income (%)		16.3%	7.1%	2.29	5.8%	2.81	6.3%	2.59	11.3%	1.44
Return on Equity (%)		9.2%	3.1%	3.02	4.0%	2.29	4.7%	1.99	5.9%	1.57
Current Ratio		23.7	2.9	8.25	13.4	1.76	5.7	4.17	27.5	0.86
Days in Net Patient Accounts Rec	ceivable	59.5	85.9	0.69	55.9	1.06	57.7	1.03	64.1	0.93
Average Payment Period		29.3	125.5	0.23	25.4	1.15	46.2	0.63	25.8	1.13
Equity Financing (%)		96.2%	57.8%	1.67	88.1%	1.09	72.7%	1.32	91.7%	1.05
Long-Term Debt to Equity Ratio		0.0	0.4	N/A	0.1	N/A	0.2	N/A	0.0	N/A
Times Interest Earned		36.7	12.0	3.05	9.8	3.77	12.2	3.00	21.3	1.72
Total Asset Turnover		0.6	0.4	1.33	0.7	0.79	0.7	0.77	0.5	1.09
Average Age of Plant (Years)		18.3	19.6	0.93	13.4	1.36	13.4	1.36	17.1	1.07
Increase (Decrease) Total Net Pa	tient Revenue	10.0%	3.9%	2.55	2.3%	4.36	3.5%	2.90	3.6%	2.76
Outpatient Gross Revenue (% of		53.0%	67.6%	0.78	56.1%	0.94	62.1%	0.85	53.0%	1.00
Net Revenue Statistics										
Inpatient Net Revenue per Discha	arge	\$30,700	\$19,469	1.58	\$27,430	1.12	\$22,156	1.39	\$34,950	0.88
Inpatient Net Revenue per Day		\$4,267	\$3,859	1.11	\$4,579	0.93	\$4,083	1.05	\$4,324	0.99
Outpatient Net Revenue per Visit		\$1,578	\$875	1.80	\$907	1.74	\$987	1.60	\$1,263	1.25
Income Statemen	t	-	As	sets		-	Liabili	ties & Fund	d Balances	
Gross Patient Revenue (GPR)	\$6,500,849,026	Cash & Ca	sh Equivalents		\$2,376,465,780	Curre	nt Liabilities			5,224,667
Less Deductions	\$4,931,715,433		Receivables		\$255,630,003		Term Debt		****	\$0
Net Patient Revenue	\$1,569,133,593	Other Rece			\$7,206,423	, •	Liabilities		\$1	,485,020
Plus Other Revenue	\$189,732,425	:			Ţ.,LUU, 12U	Sub				6,709,687
	\$1,758,866,018	Land Build	lings & Equipmen	it (Net)	\$362,821,500				ΨΠΟ	.,. 00,001
Total Revenue		sa, Dana	الماريطانه المحاسب مع حرب	/	¥55=,521,500					
Total Revenue Less Expenses		Other Asse	ts		\$94.223.839	Unres	tricted Fund Ra	lance	\$2,979	).637.86N
Total Revenue Less Expenses Non-Operating Gains/Losses	\$1,473,170,806 \$197,572	Other Asse	ts		\$94,223,839		tricted Fund Ba cted Fund Bala		\$2,979	9,637,860 \$0

## 075 Children's Wisconsin-Milwaukee Hospital

9000 W Wisconsin Ave Milwaukee, WI 53226 414-266-2000

Discharges

Inpatient Days

9,848

67,729

Fiscal Year: 01/01 to 12/31

Type: GMS

Control:

General Medical & Surgical

Other Not-For-Profit

County: N Analysis Area: N

Milwaukee Milwaukee County (2B)

**Total Births** 

Newborn Days

0

0

0

0

Volume Group:

		All GMS Ho	ospitals	Analysis 2B	Area	Volume G	roup	FY 2023 v	s. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	0.0%	61.5%	N/A	76.0%	N/A	62.5%	N/A	0.0%	N/A
Obstetrics	0.0%	41.1%	N/A	50.2%	N/A	35.5%	N/A	0.0%	N/A
Pediatrics	92.5%	67.0%	1.38	92.5%	1.00	90.3%	1.02	86.4%	1.07
Total Hospital	96.6%	61.6%	1.57	76.0%	1.27	61.3%	1.58	91.8%	1.05
Average Census (Patients)									
Adult Medical-Surgical	0.0	24.9	N/A	84.6	N/A	27.9	N/A	0.0	N/A
Obstetrics	0.0	5.0	N/A	19.6	N/A	4.2	N/A	0.0	N/A
Pediatrics	72.1	1.7	42.07	9.0	8.00	3.6	42.07	71.7	1.01
Total Hospital	185.6	44.9	4.13	130.7	1.42	54.3	3.42	192.7	0.96
Average Length of Stay (Days)									
Adult Medical-Surgical	0.0	4.5	N/A	5.4	N/A	4.4	N/A	0.0	N/A
Obstetrics	0.0	2.4	N/A	2.6	N/A	2.4	N/A	0.0	N/A
Pediatrics	3.4	3.8	0.91	3.4	1.00	3.4	1.00	3.6	0.97
Total Hospital	6.9	4.9	1.42	6.0	1.15	4.7	1.46	7.2	0.95
Surgical Operations									
Inpatient	2,864	989	2.90	2,630	1.09	1,120	2.56	2,860	1.00
Outpatient	10,245	4,208	2.43	5,126	2.00	5,321	1.93	9,260	1.11
Inpatient as % of All Surgeries	21.8%	19.0%	1.15	33.9%	0.64	17.4%	1.26	23.6%	0.93
Outpatient Visits									
Non-Emergency Visits	375,609	131,799	2.85	218,170	1.72	201,183	1.87	331,148	1.13
Emergency Visits	70,795	16,822	4.21	34,394	2.06	23,507	3.01	72,921	0.97
Full-Time Equivalents (FTEs)									
Administrators	34.0	17.5	1.94	42.7	0.80	18.1	1.87	37.0	0.92
Nurses, Licensed	1,186.1	232.9	5.09	550.7	2.15	312.2	3.80	1,016.2	1.17
Ancillary Nursing Personnel	91.3	42.6	2.14	120.2	0.76	44.9	2.03	97.8	0.93
All Other Personnel	1,634.1	453.0	3.61	947.6	1.72	592.5	2.76	1,528.3	1.07
Total FTEs	2,945.5	746.0	3.95	1,661.2	1.77	967.7	3.04	2,679.4	1.10
FTEs per 100 Patient Census (Adjusted)									
Administrators	9.8	12.3	0.80	14.4	0.68	9.7	1.01	11.1	0.88
Nurses, Licensed	341.9	163.8	2.09	185.1	1.85	167.7	2.04	305.6	1.12
Ancillary Nursing Personnel	26.3	30.0	0.88	40.4	0.65	24.1	1.09	29.4	0.89
All Other Personnel	471.0	318.6	1.48	318.5	1.48	318.3	1.48	459.6	1.02
Total FTEs	848.9	524.6	1.62	558.3	1.52	519.9	1.63	805.8	1.05
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	Nursery:	
Beds Set Up & Staffed 192	Health Maintenance			verage Beds Us		0	Bassi		0
D: 1 0.040		. Yes	_	~		•		D: 11	•

Yes

Yes

Organization (HMO)

Organization (PPO)

Preferred Provider

Discharges

Inpatient Days

# 075 Children's Wisconsin-Milwaukee Hospital

Milwaukee, WI 53226

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	5	0	0	0	0.0%	0.0	0.0
Orthopedic	5	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	5	0	0	0	0.0%	0.0	0.0
Hospice	5	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	1	78	7,668	26,321	92.5%	72.1	3.4
Obstetrics	5	0	0	0	0.0%	0.0	0.0
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency		0		0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	5	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	1	38	792	14,019	101.1%	38.4	17.7
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	1	63	709	22,391	97.4%	61.3	31.6
Other Intensive Care		13	679	4,998	105.3%	13.7	7.4
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	34	0	34.0	Surgical Personnel	30	8	33.7
Physicians & Dentists	6	8	7.1	Radiological Services Personnel	90	42	108.1
Medical & Dental Residents	7	0	7.0	Respiratory Therapists	62	24	74.3
Dental Hygienists	2	0	2.0	Occupational Therapists	17	18	27.4
Registered Nurses	784	670	1,105.6	Occupational Therapy Assistants/Aides	0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists	37	22	48.9
Licensed Practical Nurses	2	4	4.6	Physical Therapy Assistants/Aides	0	2	0.9
Ancillary Nursing Personnel	28	210	91.3	Recreational Therapists	26	5	28.7
Physician Assistants	1	0	1.0	Dietitians & Nutritionists	29	16	41.3
Nurse Practitioners	55	18	62.3	Psychologists	1	0	1.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers	33	23	40.6
Clinical Nurse Specialists	13	1	13.6	All Other Health Professionals	422	262	522.4
Health Info Mgmt-Administrators/Technicians	1	3	1.1	All Other Personnel	345	67	373.8
Pharmacy Personnel	98	62	124.4				
Clinical Laboratory Personnel	87	36	102.6		Total 2,276	1,538	2,945.5

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 075 Children's Wisconsin-Milwaukee Hospital

Milwaukee, WI 53226			All GMS Hos	spitals	Analysis Are	a	Volume Gr	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	2B Value	Ratio	6 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$6,323,178	0.4%	48.2%	0.01	47.5%	0.01	44.9%	0.01	0.4%	1.14
Medical Assistance	\$775,396,229	51.3%	14.2%	3.61	20.6%	2.48	18.0%	2.85	53.2%	0.96
Commercial	\$702,764,909	46.5%	32.4%	1.44	29.1%	1.60	32.5%	1.43	44.6%	1.04
All Other	\$27,427,071	1.8%	5.2%	0.35	2.7%	0.66	4.6%	0.40	1.8%	1.02
Deductions as % of Total Gros	ss Patient Revenue									
Medicare	\$5,736,303	0.4%	37.1%	0.01	38.0%	0.01	35.8%	0.01	0.2%	1.97
Medical Assistance	\$472,481,571	31.3%	11.2%	2.79	16.0%	1.96	14.0%	2.23	33.1%	0.94
Commercial	\$157,863,439	10.4%	14.9%	0.70	14.2%	0.73	13.9%	0.75	10.0%	1.04
Charity Care	\$4,292,652	0.3%	0.7%	0.39	1.0%	0.30	0.5%	0.53	0.2%	1.68
Bad Debt	\$7,746,448	0.5%	0.8%	0.60	0.8%	0.67	0.8%	0.62	0.4%	1.17
All Other	\$29,179,475	1.9%	3.1%	0.62	1.4%	1.36	2.9%	0.67	1.8%	1.10
Total Deductions	\$677,299,889	44.8%	67.9%	0.66	71.4%	0.63	67.9%	0.66	45.7%	0.98
Other Revenue & Net Gains of										
Other Revenue as % of Tota		6.7%	6.4%	1.05	9.2%	0.73	6.1%	1.11	6.7%	1.00
Net Gains/Losses as % of N		15.2%	11.1%	1.38	N/A	N/A	10.0%	1.53	N/A	N/A
Expenses as % of Total Exper										
Salary/Fringe Benefits	\$319,816,272	39.4%	41.6%	0.95	33.3%	1.18	43.9%	0.90	39.5%	1.00
Supplies & Services	\$409,137,667	50.3%	52.7%	0.96	61.4%	0.82	49.1%	1.02	50.2%	1.00
Capital Component	\$83,671,712	10.3%	5.7%	1.79	5.3%	1.96	6.9%	1.49	10.3%	1.00
Fiscal Statistics										:
Operating Margin (%)		9.2%	6.4%	1.44	9.2%	1.00	7.1%	1.29	11.4%	0.81
Total Hospital Net Income (%	<b>(</b> a)	10.7%	7.1%	1.50	5.8%	1.84	7.8%	1.36	8.9%	1.20
Return on Equity (%)	-,	4.1%	3.1%	1.32	4.0%	1.01	2.1%	1.93	3.1%	1.30
Current Ratio		5.6	2.9	1.96	13.4	0.42	2.2	2.55	2.7	2.11
Days in Net Patient Accounts	s Receivable	56.9	85.9	0.66	55.9	1.02	119.9	0.47	59.5	0.96
Average Payment Period		30.3	125.5	0.24	25.4	1.19	229.7	0.13	85.6	0.35
Equity Financing (%)		76.6%	57.8%	1.33	88.1%	0.87	53.3%	1.44	71.5%	1.07
Long-Term Debt to Equity Ra	atio	0.2	0.4	0.62	0.1	4.14	0.5	0.50	0.3	0.89
Times Interest Earned		8.3	12.0	0.69	9.8	0.85	9.1	0.91	6.0	1.38
Total Asset Turnover		0.4	0.4	0.88	0.7	0.52	0.3	1.40	0.4	1.03
Average Age of Plant (Years	)	10.7	19.6	0.55	13.4	0.79	25.3	0.42	9.9	1.07
Increase (Decrease) Total N		5.0%	3.9%	1.26	2.3%	2.16	4.1%	1.21	8.5%	0.59
Outpatient Gross Revenue (		44.2%	67.6%	0.65	56.1%	0.79	71.5%	0.62	40.8%	1.08
Net Revenue Statistics	70 OI 10tal OI 117	<del></del>		0.05				0.02		
Inpatient Net Revenue per D	)ischarge	\$50,944	\$19,469	2.62	\$27,430	1.86	\$18,306	2.78	\$50,352	1.01
Inpatient Net Revenue per D		\$7,100	\$3,859	1.84	\$4,579	1.55	\$3,976	1.79	\$6,832	1.04
Outpatient Net Revenue per		\$763	\$875	0.87	\$907	0.84	\$752	1.02	\$768	0.99
		ψ105 ;	•		Ψ301	; U.U-T	•			0.33
Income State Gross Patient Revenue (GPR)	\$1,511,911,387	Cook & Co	sh Equivalents	sets	¢62 217 060	Curro	ent Liabilities	lies & Full	d Balances	745 024
Less Deductions	\$677,299,889		t Receivables		\$63,217,068 \$130,006,460					2,745,024
		Other Rece					Term Debt			7,425,920
Net Patient Revenue Plus Other Revenue	\$834,611,498	Other Rece	EIVADI <del>C</del> S		\$8,710,546		Liabilities			),297,046
	\$60,179,759	lond Dulls	lingo 9 Equipmen	ot (NIo+)	<b>¢650 000 000</b>	Sub	ototal		3000	),467,990
Total Revenue	\$894,791,257		dings & Equipmer	it (INEL)	\$658,283,296	Unres	stricted Fund Da	lanco	<b>ф4 004</b>	1 272 472
Less Expenses	\$812,625,651	Other Asse	:15		\$1,531,624,093		stricted Fund Ba			1,373,473
Non-Operating Gains/Losses	\$14,782,493	Total Asset	-		<b>#0 204 044 400</b>		icted Fund Balaı			1,373,474
Net Income	\$96,948,099	Total Asset	S		\$2,391,841,463	iotal	Liabilities & Fun	a Balance	\$2,391	1,841,463

079 Froedtert Hospital

9200 W Wisconsin Ave, PO Box 26099

Milwaukee, WI 53226

414-805-3000

Fiscal Year: Type: 07/01 to 06/30 GMS County: Analysis Area: Milwaukee

General Medical & Surgical Vol

Volume Group: 7

Milwaukee County (2B)

Control:	Other	Not-F	or-Pr	ofit

		All GMS Ho	ospitals	Analysis 2B	Area	Volume G 7	roup	FY 2023 vs	s. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	83.6%	61.5%	1.36	76.0%	1.10	75.8%	1.10	86.3%	0.97
Obstetrics	52.1%	41.1%	1.27	50.2%	0.53	51.5%	1.01	50.0%	1.04
Pediatrics	0.0%	67.0%	N/A	92.5%	N/A	55.6%	N/A	0.0%	N/A
Total Hospital	81.0%	61.6%	1.32	76.0%	1.07	70.4%	1.15	84.3%	0.96
Average Census (Patients)									
Adult Medical-Surgical	350.2	24.9	14.05	84.6	4.14	100.5	3.48	355.7	0.98
Obstetrics	26.6	5.0	5.30	19.6	1.36	13.4	1.99	25.5	1.04
Pediatrics	0.0	1.7	N/A	9.0	N/A	4.8	N/A	0.0	N/A
Total Hospital	592.3	44.9	13.19	130.7	4.53	190.9	3.10	618.1	0.96
Average Length of Stay (Days)									
Adult Medical-Surgical	5.1	4.5	1.12	5.4	0.94	4.8	1.05	5.2	0.98
Obstetrics	2.6	2.4	1.06	2.6	0.99	2.5	1.03	2.5	1.02
Pediatrics	0.0	3.8	N/A	3.4	N/A	4.2	N/A	0.0	N/A
Total Hospital	5.9	4.9	1.21	6.0	0.98	5.2	1.13	6.1	0.96
Surgical Operations									
Inpatient	11,575	989	11.70	2,630	4.40	3,644	3.18	11,314	1.02
Outpatient	10,825	4,208	2.57	5,126	2.11	11,922	0.91	10,770	1.01
Inpatient as % of All Surgeries	51.7%	19.0%	2.72	33.9%	1.52	23.4%	2.21	51.2%	1.01
Outpatient Visits									
Non-Emergency Visits	913,237	131,799	6.93	218,170	4.19	419,931	2.17	895,620	1.02
Emergency Visits	52,888	16,822	3.14	34,394	1.54	42,605	1.24	52,583	1.01
Full-Time Equivalents (FTEs)									
Administrators	297.6	17.5	17.02	42.7	6.97	59.1	5.03	310.1	0.96
Nurses, Licensed	2,255.1	232.9	9.68	550.7	4.09	886.0	2.55	2,151.7	1.05
Ancillary Nursing Personnel	401.4	42.6	9.42	120.2	3.34	175.9	2.28	437.2	0.92
All Other Personnel	3,482.3	453.0	7.69	947.6	3.67	1,728.4	2.01	3,501.7	0.99
Total FTEs	6,436.5	746.0	8.63	1,661.2	3.87	2,849.5	2.26	6,400.7	1.01
FTEs per 100 Patient Census (Adjusted)									
Administrators	22.2	12.3	1.81	14.4	1.55	11.2	1.98	23.1	0.96
Nurses, Licensed	168.3	163.8	1.03	185.1	0.91	167.8	1.00	160.2	1.05
Ancillary Nursing Personnel	29.9	30.0	1.00	40.4	0.74	33.3	0.90	32.6	0.92
All Other Personnel	259.8	318.6	0.82	318.5	0.82	327.4	0.79	260.8	1.00
Total FTEs	480.2	524.6	0.92	558.3	0.86	539.8	0.89	476.7	1.01
Total Hospital:	Contract with:	_	Medi	care-certified S	wing Beds:		Newborn	Nursery:	
Beds Set Up & Staffed 731	Health Maintenance	<b>)</b>		verage Beds Us		0	Bassi	nets	32

Total Hospital:	
Beds Set Up & Staffed	731
Discharges	36,892
Inpatient Days	216,197

ntract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

Yes Medicare-certified Swin
Average Beds Used
Discharges
Inpatient Days
Yes

Newborn Nursery:

0 Bassinets 32

0 Total Births 3,554

0 Newborn Days 5,409

# **079 Froedtert Hospital** Milwaukee, WI 53226

·		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	419	25,035	127,807	83.6%	350.2	5.1
Orthopedic	1	32	1,632	10,319	88.3%	28.3	6.3
Rehabilitation & Physical Medicine	1	0	18	224	0.0%	0.6	12.4
Hospice	3	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	1	94	3,691	31,251	0.0%	85.6	8.5
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	51	3,757	9,693	52.1%	26.6	2.6
Psychiatric	2	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	2	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	1	59	1,294	17,895	83.1%	49.0	13.8
Cardiac Intensive Unit	1	20	180	6,203	85.0%	17.0	34.5
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	2	0	0	0	0.0%	0.0	0.0
Other Intensive Care	1	40	1,020	11,266	77.2%	30.9	11.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	1	16	265	1,539	26.4%	4.2	5.8

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Numbe	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Tim	e Part-Time	FTE
Administrators/Assistant Administrators	294	6	297.6	Surgical Personnel	85	30	100.4
Physicians & Dentists	0	0	0.0	Radiological Services Personnel	234	179	316.3
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	58	39	81.4
Dental Hygienists	0	0	0.0	Occupational Therapists	36	55	64.7
Registered Nurses	1,554	1,017	2,179.4	Occupational Therapy Assistants/Aides	0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists	53	55	83.2
Licensed Practical Nurses	4	4	6.2	Physical Therapy Assistants/Aides	1	8	5.0
Ancillary Nursing Personnel	159	528	401.4	Recreational Therapists	0	1	0.6
Physician Assistants	0	0	0.0	Dietitians & Nutritionists	23	20	36.1
Nurse Practitioners	0	0	0.0	Psychologists	0	0	0.0
Certified Registered Nurse Anesthetists	43	14	47.9	Social Workers	58	29	69.8
Clinical Nurse Specialists	19	5	21.7	All Other Health Professionals	714	446	949.4
Health Info Mgmt-Administrators/Technicians	8	0	8.0	All Other Personnel	1,103	335	1,288.2
Pharmacy Personnel	250	98	285.3				
Clinical Laboratory Personnel	15	2	16.9		Total 4,848	2,935	6,436.5

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

## 079 Froedtert Hospital

Milwaukee, WI 53226			All GMS Hos	spitals	Analysis Are	ea 📗	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	2B Value	Ratio	7 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$3,609,264,409	49.3%	48.2%	1.02	47.5%	1.04	48.7%	1.01	46.0%	1.07
Medical Assistance	\$1,135,490,393	15.5%	14.2%	1.09	20.6%	0.75	13.0%	1.19	15.4%	1.01
Commercial	\$2,364,645,602	32.3%	32.4%	1.00	29.1%	1.11	32.4%	1.00	32.3%	1.00
All Other	\$213,300,984	2.9%	5.2%	0.56	2.7%	1.06	5.9%	0.49	6.3%	0.46
Deductions as % of Total Gro	ss Patient Revenue ု									
Medicare	\$2,793,765,789	38.2%	37.1%	1.03	38.0%	1.00	38.0%	1.00	35.8%	1.07
Medical Assistance	\$920,411,656	12.6%	11.2%	1.12	16.0%	0.79	10.4%	1.20	12.3%	1.02
Commercial	\$1,249,760,200	17.1%	14.9%	1.14	14.2%	1.20	15.8%	1.08	16.4%	1.04
Charity Care	\$36,929,491	0.5%	0.7%	0.69	1.0%	0.53	0.8%	0.63	0.4%	1.18
Bad Debt	\$62,776,513	0.9%	0.8%	1.01	0.8%	1.12	0.8%	1.10	0.8%	1.03
All Other	\$124,157,220	1.7%	3.1%	0.54	1.4%	1.19	3.4%	0.50	2.0%	0.86
Total Deductions	\$5,187,800,869	70.8%	67.9%	1.04	71.4%	0.99	69.2%	1.02	67.7%	1.05
Other Revenue & Net Gains of	r Losses									
Other Revenue as % of Tota	al Revenue	11.2%	6.4%	1.75	9.2%	1.22	7.4%	1.53	1.6%	7.17
Net Gains/Losses as % of N	let Income	N/A	11.1%	N/A	N/A	N/A	7.6%	N/A	N/A	N/A
Expenses as % of Total Expenses										
Salary/Fringe Benefits	\$687,405,168	30.5%	41.6%	0.73	33.3%	0.91	40.0%	0.76	33.0%	0.92
Supplies & Services	\$1,466,977,069	65.0%	52.7%	1.23	61.4%	1.06	54.9%	1.18	62.0%	1.05
Capital Component	\$102,489,456	4.5%	5.7%	0.79	5.3%	0.86	5.1%	0.89	4.9%	0.92
Fiscal Statistics										
Operating Margin (%)		6.2%	6.4%	0.97	9.2%	0.67	5.8%	1.06	7.7%	0.80
Total Hospital Net Income (9	%)	3.9%	7.1%	0.55	5.8%	0.68	6.3%	0.63	5.7%	0.69
Return on Equity (%)		7.5%	3.1%	2.45	4.0%	1.86	4.7%	1.61	10.6%	0.71
Current Ratio		3.1	2.9	1.07	13.4	0.23	5.7	0.54	2.5	1.24
Days in Net Patient Account	s Receivable	52.7	85.9	0.61	55.9	0.94	57.7	0.91	49.6	1.06
Average Payment Period		18.7	125.5	0.15	25.4	0.74	46.2	0.41	24.2	0.78
Equity Financing (%)		87.7%	57.8%	1.52	88.1%	1.00	72.7%	1.21	85.4%	1.03
Long-Term Debt to Equity R	atio	0.0	0.4	0.08	0.1	0.54	0.2	0.16	0.0	0.90
Times Interest Earned		6.3	12.0	0.53	9.8	0.65	12.2	0.52	7.7	0.82
Total Asset Turnover		2.0	0.4	4.57	0.7	2.71	0.7	2.65	1.9	1.03
Average Age of Plant (Years		13.0	19.6	0.66	13.4	0.97	13.4	0.97	12.1	1.08
Increase (Decrease) Total N	let Patient Revenue	-4.1%	3.9%	N/A	2.3%	N/A	3.5%	N/A	7.9%	N/A
Outpatient Gross Revenue (	% of Total GPR)	55.3%	67.6%	0.82	56.1%	0.98	62.1%	0.89	54.0%	1.02
Net Revenue Statistics										
Inpatient Net Revenue per D	Discharge	\$30,392	\$19,469	1.56	\$27,430	1.11	\$22,156	1.37	\$30,269	1.00
Inpatient Net Revenue per D	Day	\$5,122	\$3,859	1.33	\$4,579	1.12	\$4,083	1.25	\$4,954	1.03
Outpatient Net Revenue per	· Visit	\$1,114	\$875	1.27	\$907	1.23	\$987	1.13	\$1,231	0.91
Income Stat	ement		As	sets		:	Liabili	ties & Fund	d Balances	
Gross Patient Revenue (GPR)	\$7,322,701,388	Cash & Ca	sh Equivalents		\$1,151,688	Curre	nt Liabilities		\$112	2,040,638
Less Deductions	\$5,187,800,869	Net Patient	t Receivables		\$308,170,712	Long-	Term Debt			1,377,479
Net Patient Revenue	\$2,134,900,519	Other Rece	eivables		\$14,734,645	, 0	Liabilities			,605,250
Plus Other Revenue	\$269,894,042	:			. , , -	Sub				,023,367
Total Revenue	\$2,404,794,562	Land, Build	lings & Equipmer	nt (Net)	\$883,626,845					,
Less Expenses	\$2,256,871,693	Other Asse	•	. ,	\$23,126,369	Unres	tricted Fund Ba	lance	\$1,079	786,892
•						·	-4 D-1-			
Non-Operating Gains/Losses	-\$55,742,001					: Restri	cted Fund Bala	nce	<b>\$33</b>	3,561,000

# 323 Marshfield Medical Center - Minocqua

9576 Highway 70 Minocqua, WI 54548

Fiscal Year: Type:

01/01 to 12/31 GMS

General Medical & Surgical

County: Analysis Area: Volume Group:

Oneida North Central (6)

Control: Other Not-For-Profit

		All GMS Ho	ospitals	Analysis 6	Area	Volume G 6	roup	FY 2023 vs	. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	50.2%	61.5%	0.82	56.9%	0.88	62.5%	0.80	79.6%	0.63
Obstetrics	26.9%	41.1%	0.65	33.7%	0.04	35.5%	0.76	27.7%	0.97
Pediatrics	0.0%	67.0%	N/A	64.1%	N/A	90.3%	N/A	0.0%	N/A
Total Hospital	45.6%	61.6%	0.74	51.1%	0.89	61.3%	0.74	65.9%	0.69
Average Census (Patients)									
Adult Medical-Surgical	10.0	24.9	0.40	14.9	0.68	27.9	0.36	11.1	0.90
Obstetrics	1.3	5.0	0.27	3.0	0.44	4.2	0.32	1.4	0.97
Pediatrics	0.0	1.7	N/A	2.6	N/A	3.6	N/A	0.0	N/A
Total Hospital	11.4	44.9	0.25	28.6	0.40	54.3	0.21	12.5	0.91
Average Length of Stay (Days)									
Adult Medical-Surgical	4.2	4.5	0.92	4.7	0.90	4.4	0.95	4.7	0.90
Obstetrics	2.1	2.4	0.88	2.4	0.90	2.4	0.88	2.1	1.03
Pediatrics	0.0	3.8	N/A	4.1	N/A	3.4	N/A	0.0	N/A
Total Hospital	3.8	4.9	0.77	4.1	0.91	4.7	0.80	4.1	0.92
Surgical Operations									
Inpatient	287	989	0.29	1,050	0.27	1,120	0.26	333	0.86
Outpatient	5,003	4,208	1.19	4,075	1.23	5,321	0.94	4,424	1.13
Inpatient as % of All Surgeries	5.4%	19.0%	0.29	20.5%	0.26	17.4%	0.31	7.0%	0.78
Outpatient Visits									
Non-Emergency Visits	102,015	131,799	0.77	89,194	1.14	201,183	0.51	100,776	1.01
Emergency Visits	8,750	16,822	0.52	12,167	0.72	23,507	0.37	8,999	0.97
Full-Time Equivalents (FTEs)									
Administrators	3.0	17.5	0.17	21.2	0.14	18.1	0.17	3.0	1.00
Nurses, Licensed	126.3	232.9	0.54	219.5	0.58	312.2	0.40	133.1	0.95
Ancillary Nursing Personnel	8.2	42.6	0.19	62.9	0.13	44.9	0.18	12.2	0.68
All Other Personnel	284.1	453.0	0.63	424.5	0.67	592.5	0.48	255.5	1.11
Total FTEs	421.6	746.0	0.57	728.1	0.58	967.7	0.44	403.7	1.04
FTEs per 100 Patient Census (Adjusted)									
Administrators	2.2	12.3	0.18	16.3	0.14	9.7	0.23	2.4	0.91
Nurses, Licensed	93.5	163.8	0.57	168.3	0.56	167.7	0.56	108.6	0.86
Ancillary Nursing Personnel	6.1	30.0	0.20	48.2	0.13	24.1	0.25	9.9	0.61
All Other Personnel	210.3	318.6	0.66	325.5	0.65	318.3	0.66	208.5	1.01
Total FTEs	312.1	524.6	0.59	558.3	0.56	519.9	0.60	329.5	0.95
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	Nursery:	
Beds Set Up & Staffed 25	Health Maintenance	ì		verage Beds Us		0	Bassii	•	1

Total Hospital:		Contract with:		Medicare-certified Swing Beds:		Newborn Nursery:	
Beds Set Up & Staffed	25	Health Maintenance	.,	Average Beds Used	0	Bassinets	1
Discharges	1,106	Organization (HMO)	Yes	Discharges	0	Total Births	221
Inpatient Days	4,158	Preferred Provider Organization (PPO)	Yes	Inpatient Days	0	Newborn Days	379

# 323 Marshfield Medical Center - Minocqua

Minocqua, WI 54548

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	20	875	3,667	50.2%	10.0	4.2
Orthopedic	3	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	4	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	5	231	491	26.9%	1.3	2.1
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	3	0	3.0	Surgical Personnel		4	7	6.9
Physicians & Dentists	38	14	41.5	Radiological Services Personnel		22	7	25.7
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		5	4	5.0
Dental Hygienists	0	0	0.0	Occupational Therapists		0	0	0.0
Registered Nurses	84	68	112.7	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		0	0	0.0
Licensed Practical Nurses	1	0	1.0	Physical Therapy Assistants/Aides		0	0	0.0
Ancillary Nursing Personnel	8	9	8.2	Recreational Therapists		0	0	0.0
Physician Assistants	8	4	10.4	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	5	4	6.7	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	5	8	5.9	Social Workers		1	0	1.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		60	16	66.9
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		79	19	84.7
Pharmacy Personnel	8	3	9.1					
Clinical Laboratory Personnel	15	1	16.0		Total	360	172	421.6

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 323 Marshfield Medical Center - Minocqua

323 Marshfield Medical Center - Minocqua, WI 54548			All GMS Ho	spitals	Analysis Are	a	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	6 Value	Ratio	6 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$188,393,021	59.8%	48.2%	1.24	51.9%	1.15	44.9%	1.33	59.7%	1.00
Medical Assistance	\$28,088,970	8.9%	14.2%	0.63	13.6%	0.66	18.0%	0.50	9.9%	0.90
Commercial	\$77,868,249	24.7%	32.4%	0.76	28.8%	0.86	32.5%	0.76	24.4%	1.01
All Other	\$20,434,654	6.5%	5.2%	1.24	5.7%	1.14	4.6%	1.43	6.0%	1.09
<b>Deductions as % of Total Gros</b>	ss Patient Revenue									
Medicare	\$136,989,795	43.5%	37.1%	1.17	38.3%	1.14	35.8%	1.22	39.9%	1.09
Medical Assistance	\$23,971,414	7.6%	11.2%	0.68	10.8%	0.71	14.0%	0.54	7.7%	0.98
Commercial	\$33,848,587	10.8%	14.9%	0.72	10.2%	1.06	13.9%	0.78	8.9%	1.21
Charity Care	-\$269,185	-0.1%	0.7%	N/A	0.5%	N/A	0.5%	N/A	0.3%	N/A
Bad Debt	\$2,488,415	0.8%	0.8%	0.93	0.7%	1.18	0.8%	0.95	0.8%	0.98
All Other	\$13,860,812	4.4%	3.1%	1.41	3.7%	1.18	2.9%	1.53	4.0%	1.09
Total Deductions	\$210,889,838	67.0%	67.9%	0.99	64.1%	1.05	67.9%	0.99	61.7%	1.09
Other Revenue & Net Gains of										
Other Revenue as % of Tota		0.7%	6.4%	0.11	3.3%	0.21	6.1%	0.11	1.1%	0.60
Net Gains/Losses as % of N		0.0%	11.1%	N/A	43.0%	N/A	10.0%	N/A	0.0%	N/A
Expenses as % of Total Exper										
Salary/Fringe Benefits	\$41,764,781	37.1%	41.6%	0.89	38.8%	0.95	43.9%	0.84	34.1%	1.09
Supplies & Services	\$64,873,273	57.6%	52.7%	1.09	56.2%	1.02	49.1%	1.17	61.4%	0.94
Capital Component	\$6,037,408	5.4%	5.7%	0.93	4.9%	1.09	6.9%	0.77	4.5%	1.18
Fiscal Statistics										!!!
Operating Margin (%)		-7.7%	6.4%	N/A	1.4%	N/A	7.1%	N/A	-14.9%	0.52
Total Hospital Net Income (%	<b>(</b> a)	-7.7%	7.1%	N/A	2.5%	N/A	7.8%	N/A	-14.9%	0.52
Return on Equity (%)	·,	-0.3%	3.1%	N/A	0.6%	N/A	2.1%	N/A	-0.5%	0.53
Current Ratio		0.9	2.9	0.31	1.0	0.86	2.2	0.40	1.5	0.59
Days in Net Patient Accounts	s Receivable	950.8	85.9	11.06	174.2	5.46	119.9	7.93	1,144.4	0.83
Average Payment Period	5 1 (500) Vabio	2,313.4	125.5	18.43	378.0	6.12	229.7	10.07	1,256.0	1.84
Equity Financing (%)		31.3%	57.8%	0.54	34.7%	0.90	53.3%	0.59	37.8%	0.83
Long-Term Debt to Equity Ra	atio	1.3	0.4	3.31	1.1	1.14	0.5	2.65	1.2	1.09
Times Interest Earned	atio	0.0	12.0	N/A	5.7	N/A	9.1	2.05 N/A	0.0	N/A
Total Asset Turnover		0.0	0.4	0.08	0.2	0.16	0.3	0.14	0.0	1.04
Average Age of Plant (Years	\	165.1	19.6	8.44	39.8	4.14	25.3	6.54	168.0	0.98
Increase (Decrease) Total N		-1.5%	3.9%	N/A	3.0%	N/A	4.1%	0.3 <del>4</del> N/A	-21.7%	0.90
Outpatient Gross Revenue (		91.6%			73.4%	1.25	71.5%	1.28	90.4%	1.01
Net Revenue Statistics	70 OF TOTAL GEN)	91.070	67.6%	1.35	73.470	1.49	1.1.3/9	1.40	90.470	1.0.1
Inpatient Net Revenue per D	Nicebargo	¢0 /12	\$19,469	0.48	\$16,243	0.58	\$18,306	0.51	\$15,439	0.61
		\$9,412 \$2,507	\$19,469 \$3,859	0.46	. ,				. ,	
Inpatient Net Revenue per D					\$3,215	0.78	\$3,976	0.63	\$4,030	0.62
Outpatient Net Revenue per		\$866	\$875	0.99	\$1,234	0.70	\$752	1.15	\$824	1.05
Income State				ssets	***			ities & Fun	d Balances	
Gross Patient Revenue (GPR)	\$314,784,894		sh Equivalents		-\$12,808,371		nt Liabilities			6,370,414
_ess Deductions	\$210,889,838		Receivables		\$270,627,028		Term Debt			2,290,701
Net Patient Revenue	\$103,895,056	Other Rece	eivables		\$219,577,908		Liabilities			1,289,257
Plus Other Revenue	\$726,514				<b>*</b> 440 * * * * * * * * * * * * * * * * * *	Sub	ototal		\$1,979	9,950,372
Total Revenue	\$104,621,570		lings & Equipmer	nt (Net)	\$1,113,004,986				<b>.</b>	
Less Expenses	\$112,675,462	Other Asse	ts		\$1,293,275,930		stricted Fund Ba			3,727,111
Non-Operating Gains/Losses	\$0						icted Fund Bala			5,027,856
Net Income	-\$8,053,892	Total Asset	S		\$2,883,677,481	Total	Liabilities & Fun	nd Balance	\$2,883	3,677,483

## 091 SSM Health Monroe Hospital

515 22nd Ave Monroe, WI 53566 608-324-1000 Fiscal Year: Type:

01/01 to 12/31 GMS County: Analysis Area: Green Southern (1)

461

718

General Medical & Surgical Vol

Volume Group:

Control: Other Not-For-Profit

		All GMS Ho	ospitals	Analysis 1	Area	Volume G 6	roup	FY 2023 v	s. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	54.9%	61.5%	0.89	59.9%	0.92	62.5%	0.88	35.9%	1.53
Obstetrics	24.3%	41.1%	0.59	39.5%	0.07	35.5%	0.69	19.6%	1.24
Pediatrics	0.0%	67.0%	N/A	66.9%	N/A	90.3%	N/A	0.0%	N/A
Total Hospital	48.1%	61.6%	0.78	61.8%	0.78	61.3%	0.78	32.0%	1.50
Average Census (Patients)									
Adult Medical-Surgical	22.0	24.9	0.88	26.8	0.82	27.9	0.79	14.3	1.53
Obstetrics	2.9	5.0	0.58	4.5	0.65	4.2	0.70	2.4	1.24
Pediatrics	0.0	1.7	N/A	2.8	N/A	3.6	N/A	0.0	N/A
Total Hospital	27.9	44.9	0.62	55.6	0.50	54.3	0.51	18.6	1.50
Average Length of Stay (Days)									
Adult Medical-Surgical	3.9	4.5	0.85	4.5	0.86	4.4	0.88	4.5	0.87
Obstetrics	2.1	2.4	0.87	2.6	0.82	2.4	0.88	2.1	1.03
Pediatrics	0.0	3.8	N/A	4.6	N/A	3.4	N/A	0.0	N/A
Total Hospital	3.7	4.9	0.76	5.1	0.72	4.7	0.78	3.7	0.99
Surgical Operations									
Inpatient	566	989	0.57	948	0.60	1,120	0.51	490	1.16
Outpatient	3,276	4,208	0.78	4,423	0.74	5,321	0.62	3,206	1.02
Inpatient as % of All Surgeries	14.7%	19.0%	0.77	17.6%	0.83	17.4%	0.85	13.3%	1.11
Outpatient Visits									
Non-Emergency Visits	344,506	131,799	2.61	185,542	1.86	201,183	1.71	362,829	0.95
Emergency Visits	19,502	16,822	1.16	18,373	1.06	23,507	0.83	18,801	1.04
Full-Time Equivalents (FTEs)									
Administrators	6.0	17.5	0.34	18.2	0.33	18.1	0.33	10.7	0.56
Nurses, Licensed	187.4	232.9	0.80	281.6	0.67	312.2	0.60	295.7	0.63
Ancillary Nursing Personnel	0.0	42.6	N/A	39.5	N/A	44.9	N/A	0.0	N/A
All Other Personnel	520.0	453.0	1.15	649.6	0.80	592.5	0.88	645.8	0.81
Total FTEs	713.4	746.0	0.96	989.0	0.72	967.7	0.74	952.2	0.75
FTEs per 100 Patient Census (Adjusted)									
Administrators	3.5	12.3	0.28	11.4	0.31	9.7	0.36	8.0	0.44
Nurses, Licensed	109.3	163.8	0.67	176.3	0.62	167.7	0.65	220.3	0.50
Ancillary Nursing Personnel	0.0	30.0	N/A	24.8	N/A	24.1	N/A	0.0	N/A
All Other Personnel	303.3	318.6	0.95	406.7	0.75	318.3	0.95	481.1	0.63
Total FTEs	416.1	524.6	0.79	619.1	0.67	519.9	0.80	709.5	0.59
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	Nursery:	
Beds Set Up & Staffed 58	Health Maintenance			verage Beds Us		0	Bassir	•	10
•		- Vac		•					

Beds Set Up & Staffed 58
Discharges 2,776
Inpatient Days 10,174

ntract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

Yes Yes dicare-certified Swing Beds:Newborn Nursery:Average Beds Used0BassinetsDischarges0Total BirthsInpatient Days0Newborn Days

# 091 SSM Health Monroe Hospital

Monroe, WI 53566

,		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	40	2,063	8,019	54.9%	22.0	3.9
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	5	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	12	504	1,066	24.3%	2.9	2.1
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	1	6	209	1,089	49.7%	3.0	5.2
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	6	0	6.0	Surgical Personnel		2	0	2.0
Physicians & Dentists	53	27	80.5	Radiological Services Personnel		25	18	32.0
Medical & Dental Residents	9	0	9.0	Respiratory Therapists		6	4	8.1
Dental Hygienists	0	0	0.0	Occupational Therapists		2	2	2.8
Registered Nurses	146	99	165.6	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	1	0.0	Physical Therapists		11	6	14.5
Licensed Practical Nurses	4	7	4.0	Physical Therapy Assistants/Aides		1	2	2.4
Ancillary Nursing Personnel	0	0	0.0	Recreational Therapists		0	0	0.0
Physician Assistants	3	5	3.8	Dietitians & Nutritionists		3	0	3.0
Nurse Practitioners	15	12	15.8	Psychologists		2	0	2.0
Certified Registered Nurse Anesthetists	2	0	2.0	Social Workers		0	2	0.6
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		69	41	75.8
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		165	85	190.1
Pharmacy Personnel	33	4	33.0					
Clinical Laboratory Personnel	16	1	16.8		Total	615	352	713.4

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

# 091 SSM Health Monroe Hospital

Monroe, WI 53566			All GMS Hos	spitals	Analysis Are	a	Volume Gr	roup	FY 2023	vs. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	1 Value	Ratio	6 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$348,083,257	50.7%	48.2%	1.05	43.0%	1.18	44.9%	1.13	50.3%	1.01
Medical Assistance	\$84,755,355	12.3%	14.2%	0.87	12.2%	1.01	18.0%	0.69	12.1%	1.02
Commercial	\$237,821,173	34.6%	32.4%	1.07	35.7%	0.97	32.5%	1.06	35.5%	0.98
All Other	\$16,481,579	2.4%	5.2%	0.46	9.2%	0.26	4.6%	0.53	2.2%	1.10
Deductions as % of Total Gro	oss Patient Revenue									
Medicare	\$276,798,691	40.3%	37.1%	1.09	33.3%	1.21	35.8%	1.13	37.6%	1.07
Medical Assistance	\$77,010,717	11.2%	11.2%	1.00	9.7%	1.15	14.0%	0.80	9.6%	1.16
Commercial	\$126,870,278	18.5%	14.9%	1.24	17.9%	1.03	13.9%	1.33	19.0%	0.97
Charity Care	\$4,393,150	0.6%	0.7%	0.88	0.6%	1.03	0.5%	1.20	0.6%	1.04
Bad Debt	-\$33,615	0.0%	0.8%	N/A	0.9%	N/A	0.8%	N/A	0.6%	N/A
All Other	\$6,077,849	0.9%	3.1%	0.28	5.1%	0.17	2.9%	0.31	1.8%	0.49
Total Deductions	\$491,117,070	71.5%	67.9%	1.05	67.5%	1.06	67.9%	1.05	69.3%	1.03
Other Revenue & Net Gains of										
Other Revenue as % of Total		5.6%	6.4%	0.87	3.6%	1.53	6.1%	0.91	4.4%	1.27
Net Gains/Losses as % of N	Net Income	81.6%	11.1%	7.37	53.3%	1.53	10.0%	8.17	103.5%	0.79
Expenses as % of Total Expe										
Salary/Fringe Benefits	\$108,242,091	53.1%	41.6%	1.28	45.0%	1.18	43.9%	1.21	54.2%	0.98
Supplies & Services	\$85,918,385	42.2%	52.7%	0.80	48.7%	0.87	49.1%	0.86	39.2%	1.08
Capital Component	\$9,613,704	4.7%	5.7%	0.82	6.4%	0.74	6.9%	0.68	6.7%	0.71
Fiscal Statistics	4									
Operating Margin (%)		1.8%	6.4%	0.29	3.7%	0.49	7.1%	0.26	0.2%	8.96
Total Hospital Net Income (	%)	9.1%	7.1%	1.29	7.7%	1.19	7.8%	1.17	-6.2%	N/A
Return on Equity (%)	,	3.3%	3.1%	1.08	3.8%	0.86	2.1%	1.57	-1.6%	N/A
Current Ratio		17.3	2.9	6.03	3.0	5.71	2.2	7.85	23.8	0.73
Days in Net Patient Accoun	ts Receivable	57.5	85.9	0.67	65.9	0.87	119.9	0.48	75.7	0.76
Average Payment Period		38.6	125.5	0.31	98.2	0.39	229.7	0.17	39.0	0.99
Equity Financing (%)		41.9%	57.8%	0.73	50.5%	0.83	53.3%	0.79	32.2%	1.30
Long-Term Debt to Equity R	Ratio	0.0	0.4	N/A	0.4	N/A	0.5	N/A	0.3	N/A
Times Interest Earned		-111,300.5	12.0	N/A	9.1	N/A	9.1	N/A	-4.1	27,050.26
Total Asset Turnover		0.3	0.4	0.78	0.5	0.70	0.3	1.25	0.3	1.21
Average Age of Plant (Years	s)	6.0	19.6	0.31	15.8	0.38	25.3	0.24	4.3	1.39
Increase (Decrease) Total N		0.4%	3.9%	0.10	7.9%	0.05	4.1%	0.09	2.0%	0.19
Outpatient Gross Revenue		83.6%	67.6%	1.24	64.7%	1.29	71.5%	1.17	86.2%	0.97
Net Revenue Statistics	(									
Inpatient Net Revenue per I	Discharge	\$12,761	\$19,469	0.66	\$21,761	0.59	\$18,306	0.70	\$16,898	0.76
Inpatient Net Revenue per I		\$3,456	\$3,859	0.90	\$4,214	0.82	\$3,976	0.87	\$4,561	0.76
Outpatient Net Revenue pe		\$441	\$875	0.50	\$819	0.54	\$752	0.59	\$441	1.00
Income Stat		1	•	sets	*	:			d Balances	
Gross Patient Revenue (GPR)	\$687,141,364	Cash & Ca	sh Equivalents		\$662,261	Curre	nt Liabilities			20,607,326
Less Deductions	\$491,117,070		t Receivables		\$30,861,118		Term Debt		•	\$0
Net Patient Revenue	\$196,024,294				\$1,108,053		Liabilities		\$3	40,283,215
Plus Other Revenue	\$11,523,980				Ţ.,100,000		total			60,890,541
Total Revenue	\$207,548,274		dings & Equipmen	nt (Net)	\$118,569,510				Ψ	23,003,017
Less Expenses	\$203,774,180			( )	\$470,003,771	Unres	stricted Fund Ba	lance	.\$2	60,314,172
Non-Operating Gains/Losses	\$16,705,374	and the second s	· <del></del>		ψ 0,000,111		icted Fund Balai			\$6,456,487
Net Income	\$20,479,468		s		\$621,204,713		Liabilities & Fun			21,204,713
1,57 111001110	Ψ20, 410, 400	10.017.0301	.0		ΨυΣ 1,Συπ,1 10	iolai	LIGDINGOO Q I UII	a Dalariot	ΨΟ	, _ o r, r 10

# 331 Aurora Medical Center - Mount Pleasant

13250 Washington Avenue Mount Pleasant, WI 53177

Fiscal Year: 01/01 to 12/31 Type:

GMS

Analysis Area: General Medical & Surgical

County: Racine

Southeastern (2A)

Volume Group:

Control: (	Other Not-For-Profit

-		All CMC Ha		A = = 1. /= i=	^ na a	\/al		EV 2022	
		All GMS Ho	ospitais	Analysis	Area	Volume G	roup	FY 2023	VS.
				2A		4			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	54.7%	61.5%	0.89	63.8%	0.86	42.9%	1.28	0.0%	N/A
Obstetrics	0.0%	41.1%	N/A	44.7%	N/A	20.5%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	51.6%	61.6%	0.84	63.4%	0.81	39.2%	1.31	0.0%	N/A
Average Census (Patients)									
Adult Medical-Surgical	26.3	24.9	1.05	22.9	1.15	9.2	2.85	0.0	N/A
Obstetrics	0.0	5.0	N/A	5.1	N/A	1.1	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	30.9	44.9	0.69	42.7	0.72	12.6	2.46	0.0	N/A
Average Length of Stay (Days)									
Adult Medical-Surgical	4.1	4.5	0.89	4.3	0.94	3.7	1.09	0.0	N/A
Obstetrics	0.0	2.4	N/A	2.3	N/A	2.0	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	0.0	N/A	2.0	N/A	0.0	N/A
Total Hospital	4.4	4.9	0.90	4.5	0.98	3.8	1.16	0.0	N/A
Surgical Operations									
Inpatient	532	989	0.54	1,038	0.51	224	2.38	0	N/A
Outpatient	2,183	4,208	0.52	4,019	0.54	2,033	1.07	0	N/A
Inpatient as % of All Surgeries	19.6%	19.0%	1.03	20.5%	0.95	9.9%	1.98	0.0%	N/A
Outpatient Visits									
Non-Emergency Visits	47,590	131,799	0.36	117,094	0.41	77,115	0.62	0	N/A
Emergency Visits	21,498	16,822	1.28	18,746	1.15	11,550	1.86	0	N/A
Full-Time Equivalents (FTEs)									
Administrators	6.0	17.5	0.34	14.2	0.42	10.6	0.57	0.0	N/A
Nurses, Licensed	159.3	232.9	0.68	188.0	0.85	97.4	1.64	0.0	N/A
Ancillary Nursing Personnel	54.1	42.6	1.27	37.4	1.45	15.0	3.62	0.0	N/A
All Other Personnel	306.7	453.0	0.68	333.2	0.92	210.0	1.46	0.0	N/A
Total FTEs	526.1	746.0	0.71	572.8	0.92	333.0	1.58	0.0	N/A
FTEs per 100 Patient Census (Adjusted)									
Administrators	6.2	12.3	0.51	10.1	0.62	15.0	0.41	0.0	N/A
Nurses, Licensed	165.4	163.8	1.01	134.3	1.23	138.1	1.20	0.0	N/A
Ancillary Nursing Personnel	56.2	30.0	1.88	26.7	2.10	21.2	2.65	0.0	N/A
All Other Personnel	318.5	318.6	1.00	238.0	1.34	297.9	1.07	0.0	N/A
Total FTEs	546.3	524.6	1.04	409.2	1.34	472.2	1.16	0.0	N/A
Total Hospital:	Contract with:		Med	care-certified S	wing Beds:		Newborn	Nursery:	
Beds Set Up & Staffed 60	Health Maintenance			verage Beds Us		0	Bassir	•	0
Discharges 2 F0F	Onnonination (LIMO	、 Yes		Nicoborges		0	Total [	Dirtho	0

Discharges . 2,585 Inpatient Days 11,290

Organization (HMO) Preferred Provider Organization (PPO)

Yes Yes Discharges Inpatient Days

0 Total Births 0 0 Newborn Days 0

# 331 Aurora Medical Center - Mount Pleasant

Mount Pleasant, WI 53177

,		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	48	2,358	9,583	54.7%	26.3	4.1
Orthopedic	1	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	2	0	0	0	0.0%	0.0	0.0
Pediatric, acute	4	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	1	12	234	1,707	39.0%	4.7	7.3
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	1	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	6	0	6.0	Surgical Personnel		11	8	13.9
Physicians & Dentists	19	15	22.1	Radiological Services Personnel		30	14	35.5
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		8	10	9.7
Dental Hygienists	0	0	0.0	Occupational Therapists		5	0	5.0
Registered Nurses	122	45	143.7	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		11	4	13.9
Licensed Practical Nurses	1	0	1.0	Physical Therapy Assistants/Aides		1	0	1.0
Ancillary Nursing Personnel	37	35	54.1	Recreational Therapists		0	0	0.0
Physician Assistants	4	2	4.7	Dietitians & Nutritionists		0	1	0.6
Nurse Practitioners	8	3	8.6	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	6	0	6.0	Social Workers		2	0	2.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		24	12	26.3
Health Info Mgmt-Administrators/Technicians	4	0	4.0	All Other Personnel		88	56	110.7
Pharmacy Personnel	12	12	14.4					
Clinical Laboratory Personnel	25	2	26.1		Total	438	225	526.1

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 331 Aurora Medical Center - Mount Pleasant

lount Pleasant, WI 53177			All GMS Ho	spitals	Analysis Are	ea	Volume G	roup	FY 2023	3 vs.
elected Financial Statistics		FY 2023	Value	Ratio	2A Value	Ratio	4 Value	Ratio	FY	Rat
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$210,614,322	50.7%	48.2%	1.05	53.0%	0.96	47.9%	1.06	0.0%	N/
Medical Assistance	\$56,340,916	13.6%	14.2%	0.95	11.4%	1.19	13.8%	0.98	0.0%	N/
Commercial	\$130,723,615	31.5%	32.4%	0.97	32.8%	0.96	33.5%	0.94	0.0%	N
All Other	\$17,908,240	4.3%	5.2%	0.82	2.8%	1.54	4.8%	0.90	0.0%	N
<b>Deductions as % of Total Gro</b>	ss Patient Revenue									
Medicare	\$175,293,807	42.2%	37.1%	1.14	43.5%	0.97	33.7%	1.25	0.0%	N
Medical Assistance	\$51,072,158	12.3%	11.2%	1.10	9.4%	1.31	10.5%	1.17	0.0%	N
Commercial	\$67,639,849	16.3%	14.9%	1.09	15.9%	1.03	14.1%	1.15	0.0%	N
Charity Care	\$2,745,724	0.7%	0.7%	0.91	0.8%	0.80	0.6%	1.08	0.0%	N
Bad Debt	\$5,414,874	1.3%	0.8%	1.54	0.9%	1.45	1.0%	1.26	0.0%	N
All Other	\$9,387,314	2.3%	3.1%	0.72	1.8%	1.29	2.9%	0.77	0.0%	N
Total Deductions	\$311,553,726	75.0%	67.9%	1.10	72.2%	1.04	62.8%	1.19	0.0%	N
Other Revenue & Net Gains o										
Other Revenue as % of Total		0.6%	6.4%	0.10	4.3%	0.15	6.2%	0.10	0.0%	N
Net Gains/Losses as % of N	et Income	N/A	11.1%	N/A	N/A	N/A	28.7%	N/A	0.0%	N
Expenses as % of Total Exper							<del></del>			
Salary/Fringe Benefits	\$35,565,457	40.4%	41.6%	0.97	38.8%	1.04	47.2%	0.86	0.0%	N
Supplies & Services	\$43,146,854	49.0%	52.7%	0.93	53.3%	0.92	46.1%	1.06	0.0%	N
Capital Component	\$9,292,356	10.6%	5.7%	1.84	7.9%	1.33	6.7%	1.58	0.0%	
Fiscal Statistics						!	9: : /3			
Operating Margin (%)		15.9%	6.4%	2.50	9.2%	1.74	6.7%	2.39	0.0%	Ν
Total Hospital Net Income (%	<b>6</b> )	15.9%	7.1%	2.24	8.1%	1.96	9.1%	1.75	0.0%	N
Return on Equity (%)	• /	4.6%	3.1%	1.52	4.9%	0.95	4.6%	1.01	0.0%	N
Current Ratio		36.2	2.9	12.61	12.4	2.93	14.3	2.54	0.0	N
Days in Net Patient Account	s Receivable	60.6	85.9	0.70	50.4	1.20	49.3	1.23	0.0	N
Average Payment Period	o i todolivablo	32.2	125.5	0.26	31.3	1.03	35.0	0.92	0.0	N
Equity Financing (%)		97.9%	57.8%	1.70	85.9%	1.14	57.4%	1.71	0.0%	N
Long-Term Debt to Equity R	atio	0.0	0.4	0.00	0.1	0.02	0.1	0.01	0.0	N
Times Interest Earned	ano	0.0	12.0	N/A	8.8	N/A	16.7	N/A	0.0	N
Total Asset Turnover		0.3	0.4	0.68	0.6	0.48	0.5	0.59	0.0	N
Average Age of Plant (Years	-1	6.8	19.6	0.35	11.9	0.57	11.3	0.61	0.0	N
Increase (Decrease) Total N		61.4%	3.9%	15.58	0.8%	73.64	3.0%	20.64	0.0%	N
Outpatient Gross Revenue (		68.2%	67.6%	1.01	68.7%	0.99	82.2%	0.83	N/A	N
Net Revenue Statistics	70 OF TOTAL OF TO		07.070	1.9.1	00.7.70		02.270		!!/.	!?
Inpatient Net Revenue per D	Nischarge	\$14,877	\$19,469	0.76	\$14,690	1.01	\$12,086	1.23	\$0	Ν
Inpatient Net Revenue per D		\$3,438	\$3,859	0.70	\$3,206	1.07	\$3,093	1.11	\$0 \$0	N
Outpatient Net Revenue per		\$1,028	\$875	1.17	\$746	1.38	\$740	1.39	\$0 \$0	N
		φ1,020 :		-	φ140	1.30				- 1
Income State		01-00-		sets	<b>#000 070 000</b>			ities & Fund		, ,,,,,
ross Patient Revenue (GPR)	\$415,587,094		sh Equivalents		\$232,270,996		nt Liabilities			7,000,6
ess Deductions	\$311,553,726		Receivables		\$17,261,772	,	Term Debt		;	\$308,9
Net Patient Revenue	\$104,033,368	Other Rece	eivables		\$51,256		Liabilities		4-	\$81,9
us Other Revenue	\$654,292			( /N	0405 405 400	Sub	total		\$7	7,391,5
Total Revenue	\$104,687,661		ings & Equipmer	it (Net)	\$105,105,163		<del></del>		* = -	
ess Expenses	\$88,004,667	Other Asse	ts		\$4,038,457		tricted Fund Ba		\$351	,336,0
on-Operating Gains/Losses	-\$7,800						cted Fund Bala			
Net Income	\$16,675,194	<ul> <li>Total Asset</li> </ul>	_		\$358,727,644	Total	Liabilities & Fun	d Dolongo	<b>ゆった</b> の	3,727,6

# 334 ProHealth Care Waukesha Memorial Hospital - Mukwonago

240 Maple Avenue Mukwonago, WI 53149

Fiscal Year: Type:

10/01 to 09/30 GMS

County: General Medical & Surgical

Analysis Area: Volume Group:

Waukesha Southeastern (2A)

262-363-1901		Contr	ol: C	ther Not-For-Pro	ofit				
		All GMS Ho	ospitals	Analysis Area Volume Group 2A 3		roup	FY 2023 vs.		
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY	Rat
Occupancy Rate (%) Adult Medical-Surgical	25.8%	61.5%	0.42	63.8%	0.40 N/A	32.8% 18.0%	0.79 N/A	0.0%	N/

			·	2A		3	·		
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	25.8%	61.5%	0.42	63.8%	0.40	32.8%	0.79	0.0%	N/A
Obstetrics	0.0%	41.1%	N/A	44.7%	N/A	18.9%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	25.8%	61.6%	0.42	63.4%	0.41	35.7%	0.72	0.0%	N/A
Average Census (Patients)									
Adult Medical-Surgical	4.7	24.9	0.19	22.9	0.20	5.6	0.83	0.0	N/A
Obstetrics	0.0	5.0	N/A	5.1	N/A	0.8	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	4.7	44.9	0.10	42.7	0.11	8.1	0.58	0.0	N/A
Average Length of Stay (Days)									
Adult Medical-Surgical	3.5	4.5	0.78	4.3	0.81	3.8	0.93	0.0	N/A
Obstetrics	0.0	2.4	N/A	2.3	N/A	2.1	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	2.8	4.9	0.57	4.5	0.62	3.8	0.73	0.0	N/A
Surgical Operations									
Inpatient	0	989	N/A	1,038	N/A	135	N/A	0	N/A
Outpatient	0	4,208	N/A	4,019	N/A	1,616	N/A	0	N/A
Inpatient as % of All Surgeries	0.0%	19.0%	N/A	20.5%	N/A	7.7%	N/A	0.0%	N/A
Outpatient Visits									
Non-Emergency Visits	12,696	131,799	0.10	117,094	0.11	55,406	0.23	0	N/A
Emergency Visits	11,910	16,822	0.71	18,746	0.64	8,784	1.36	0	N/A
Full-Time Equivalents (FTEs)									
Administrators	0.0	17.5	N/A	14.2	N/A	10.8	N/A	0.0	N/A
Nurses, Licensed	36.9	232.9	0.16	188.0	0.20	65.3	0.57	0.0	N/A
Ancillary Nursing Personnel	10.1	42.6	0.24	37.4	0.27	8.4	1.20	0.0	N/A
All Other Personnel	97.2	453.0	0.21	333.2	0.29	151.7	0.64	0.0	N/A
Total FTEs	144.2	746.0	0.19	572.8	0.25	236.3	0.61	0.0	N/A
FTEs per 100 Patient Census (Adjusted)									
Administrators	0.0	12.3	N/A	10.1	N/A	21.5	N/A	0.0	N/A
Nurses, Licensed	60.8	163.8	0.37	134.3	0.45	129.7	0.47	0.0	N/A
Ancillary Nursing Personnel	16.6	30.0	0.56	26.7	0.62	16.8	0.99	0.0	N/A
All Other Personnel	160.2	318.6	0.50	238.0	0.67	301.4	0.53	0.0	N/A
Total FTEs	237.7	524.6	0.45	409.2	0.58	469.3	0.51	0.0	N/A

		_					
Total Hospital:		Contract with:		Medicare-certified Swing Beds:		Newborn Nursery:	
Beds Set Up & Staffed	18	Health Maintenance		Average Beds Used	0	Bassinets	0
Discharges	612	Organization (HMO)	Yes	Discharges	0	Total Births	0
Inpatient Days	1,698	Preferred Provider Organization (PPO)	Yes	Inpatient Days	0	Newborn Days	0

# 334 ProHealth Care Waukesha Memorial Hospital - Mukwonago

Mukwonago, WI 53149

3		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	09/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	2	18	481	1,698	25.8%	4.7	3.5
Orthopedic	5	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	5	0	0	0	0.0%	0.0	0.0
Hospice	5	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	5	0	0	0	0.0%	0.0	0.0
Obstetrics	5	0	0	0	0.0%	0.0	0.0
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	5	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5_	0	0_	0_	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Num	ber	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-T	īme I	Part-Time	FTE
Administrators/Assistant Administrators	0	0	0.0	Surgical Personnel	4	4	2	5.3
Physicians & Dentists	0	0	0.0	Radiological Services Personnel	-	7	10	10.9
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	2	2	2	2.6
Dental Hygienists	0	0	0.0	Occupational Therapists	2	2	2	3.1
Registered Nurses	23	28	35.9	Occupational Therapy Assistants/Aides	(	)	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists	(	9	4	10.9
Licensed Practical Nurses	1	0	1.0	Physical Therapy Assistants/Aides	(	)	0	0.0
Ancillary Nursing Personnel	7	15	10.1	Recreational Therapists	(	)	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists	(	)	0	0.0
Nurse Practitioners	0	0	0.0	Psychologists	(	)	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers	(	)	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals	16	3	7	18.3
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel	25	5	15	30.6
Pharmacy Personnel	3	7	7.4					
Clinical Laboratory Personnel	5	4	7.2		Total 10	5	97	144.2

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 334 ProHealth Care Waukesha Memorial Hospital - Mukwonago

Mukwonago, WI 53149			All GMS Hos	spitals	Analysis		Volume G	roup	FY 2023	3 vs.
Selected Financial Statistics		FY 2023	Value	Ratio	2A Value	Ratio	3 Value	Ratio	FY	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$122,185,312	53.5%	48.2%	1.11	53.0%	1.01	50.4%	1.06	0.0%	N/A
Medical Assistance	\$13,930,540	6.1%	14.2%	0.43	11.4%	0.54	11.9%	0.51	0.0%	N/A
Commercial	\$91,908,511	40.3%	32.4%	1.24	32.8%	1.23	34.9%	1.15	0.0%	N/A
All Other	\$185,529	0.1%	5.2%	0.02	2.8%	0.03	2.7%	0.03	0.0%	N/A
Deductions as % of Total Gros	ss Patient Revenue									
Medicare	\$105,700,095	46.3%	37.1%	1.25	43.5%	1.06	34.8%	1.33	0.0%	N/A
Medical Assistance	\$12,889,835	5.6%	11.2%	0.50	9.4%	0.60	8.4%	0.67	0.0%	N/A
Commercial	\$46,024,462	20.2%	14.9%	1.35	15.9%	1.27	13.4%	1.51	0.0%	N/A
Charity Care	\$1,679,568	0.7%	0.7%	1.01	0.8%	0.89	0.7%	1.07	0.0%	N/A
Bad Debt	\$0	0.0%	0.8%	N/A	0.9%	N/A	1.0%	N/A	0.0%	N/A
All Other	\$0	0.0%	3.1%	N/A	1.8%	N/A	1.9%	N/A	0.0%	N/A
Total Deductions	\$166,293,960	72.9%	67.9%	1.07	72.2%	1.01	60.1%	1.21	0.0%	N/A
Other Revenue & Net Gains or										
Other Revenue as % of Tota		3.8%	6.4%	0.59	4.3%	0.88	3.7%	1.03	0.0%	N/A
Net Gains/Losses as % of No	et Income	0.0%	11.1%	N/A	N/A	N/A	21.8%	N/A	0.0%	N/A
Expenses as % of Total Expen										
Salary/Fringe Benefits	\$14,279,022	34.6%	41.6%	0.83	38.8%	0.89	46.1%	0.75	0.0%	N/A
Supplies & Services	\$19,473,241	47.1%	52.7%	0.90	53.3%	0.88	46.6%	1.01	0.0%	N/A
Capital Component	\$7,552,129	18.3%	5.7%	3.18	7.9%	2.31	7.3%	2.52	0.0%	N/A
Fiscal Statistics										
Operating Margin (%)		35.8%	6.4%	5.62	9.2%	3.91	8.5%	4.19	0.0%	N/A
Total Hospital Net Income (%	ó)	35.8%	7.1%	5.04	8.1%	4.41	10.7%	3.36	0.0%	N/A
Return on Equity (%)	-,	0.0%	3.1%	N/A	4.9%	N/A	2.9%	N/A	0.0%	N/A
Current Ratio		0.0	2.9	N/A	12.4	N/A	1.7	N/A	0.0	N/A
Days in Net Patient Accounts	s Receivable	0.0	85.9	N/A	50.4	N/A	136.5	N/A	0.0	N/A
Average Payment Period		0.0	125.5	N/A	31.3	N/A	286.0	N/A	0.0	N/A
Equity Financing (%)		0.0%	57.8%	N/A	85.9%	N/A	49.5%	N/A	0.0%	N/A
Long-Term Debt to Equity Ra	atio	0.0	0.4	N/A	0.1	N/A	0.6	N/A	0.0	N/A
Times Interest Earned		27.0	12.0	2.25	8.8	3.06	15.7	1.73	0.0	N/A
Total Asset Turnover		0.0	0.4	N/A	0.6	N/A	0.3	N/A	0.0	N/A
Average Age of Plant (Years	)	0.0	19.6	N/A	11.9	N/A	26.1	N/A	0.0	N/A
Increase (Decrease) Total No		21.0%	3.9%	5.33	0.8%	25.21	9.7%	2.17	0.0%	N/A
Outpatient Gross Revenue (		90.6%	67.6%	1.34	68.7%	1.32	84.3%	1.08	N/A	N/A
Net Revenue Statistics	(* 5). 1939. St. 137									
Inpatient Net Revenue per D	ischarge	\$9,508	\$19,469	0.49	\$14,690	0.65	\$14.823	0.64	\$0	N/A
Inpatient Net Revenue per D		\$2,797	\$3,859	0.72	\$3,206	0.87	\$3,524	0.79	\$0	N/A
Outpatient Net Revenue per		\$2,280	\$875	2.61	\$746	3.05	\$832	2.74	\$0	N/A
		ψ2,200	1	-	Ψ/ 10	;			d Balances	14/7 (
Income State	\$228,209,892	Cash & Ca		sets		en : Curro	nt Liabilities	illes & Full	u Dalalices	\$0
Gross Patient Revenue (GPR)			sh Equivalents t Receivables							
Less Deductions	\$166,293,960 \$61,015,032					, •	Term Debt			\$0 \$0
Net Patient Revenue Plus Other Revenue	\$61,915,932	Other Rece	ervables				Liabilities total			\$0 \$0
Total Revenue	\$2,434,262 \$64,350,104	Land Duile	lings & Equipmen	ot (Not)		\$0 :	เบเสเ			<b>\$</b> U
	\$64,350,194		lings & Equipmer	it (INEL)			stricted Fund De	lanco		<b>ተ</b> ለ
Less Expenses	\$41,304,392	Other Asse	:15				stricted Fund Bala			\$0 \$0
Non-Operating Gains/Losses	\$0 \$22,045,802	Total Asset	•				icted Fund Bala			\$0 \$0
Net Income	\$23,045,802	Total Asset	S			\$0 Total	Liabilities & Fun	iu baiance		\$0

# 194 Children's Wisconsin-Fox Valley Hospital

130 Second Street, PO Box 476

Neenah, WI 54956

920-969-7900

Organization (PPO)

Fiscal Year: 01/01 to 12/31

Type: GMS

Control:

General Medical & Surgical Other Not-For-Profit

County: Analysis Area: Winnebago

Lake Winnebago (3)

Volume Group:

			All GMS Ho	spitals	Analysis A	Area	Volume G	roup	FY 2023 vs	5. 2022
					3		1			
Selected Utilization Statistics		FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)										
Adult Medical-Surgical		0.0%	61.5%	N/A	60.2%	N/A	13.7%	N/A	0.0%	N/A
Obstetrics		0.0%	41.1%	N/A	34.1%	N/A	0.0%	N/A	0.0%	N/A
Pediatrics		95.3%	67.0%	1.42	39.5%	2.41	95.3%	1.00	59.0%	1.61
Total Hospital		74.5%	61.6%	1.21	57.4%	1.30	19.0%	3.92	87.6%	0.85
Average Census (Patients)										
Adult Medical-Surgical		0.0	24.9	N/A	23.5	N/A	1.7	N/A	0.0	N/A
Obstetrics		0.0	5.0	N/A	4.7	N/A	0.0	N/A	0.0	N/A
Pediatrics		2.9	1.7	1.67	0.5	5.43	0.3	1.67	2.4	1.21
Total Hospital		15.6	44.9	0.35	34.4	0.45	2.5	6.33	14.9	1.05
Average Length of Stay (Days)										
Adult Medical-Surgical		0.0	4.5	N/A	4.0	N/A	3.5	N/A	0.0	N/A
Obstetrics		0.0	2.4	N/A	2.4	N/A	0.0	N/A	0.0	N/A
Pediatrics		3.2	3.8	0.86	3.3	0.98	3.2	1.00	2.5	1.29
Total Hospital		9.6	4.9	1.97	4.2	2.28	4.4	2.16	8.9	1.07
Surgical Operations										
Inpatient		0	989	N/A	966	N/A	63	N/A	0	N/A
Outpatient		0	4,208	N/A	5,983	N/A	1,640	N/A	0	N/A
Inpatient as % of All Surgeries	3	0.0%	19.0%	N/A	13.9%	N/A	3.7%	N/A	0.0%	N/A
Outpatient Visits										
Non-Emergency Visits		4,248	131,799	0.03	87,094	0.05	15,186	0.28	19,492	0.22
Emergency Visits		0	16,822	N/A	15,140	N/A	3,910	N/A	0	N/A
Full-Time Equivalents (FTEs)						0.07	4.0			
Administrators		3.0	17.5	0.17	11.2	0.27	1.9	1.60	2.0	1.50
Nurses, Licensed		54.3	232.9	0.23	165.8	0.33	31.3	1.74	63.4	0.86
Ancillary Nursing Personnel		2.6	42.6	0.06	14.8	0.18	6.3	0.41	5.1	0.51
All Other Personnel		55.3	453.0	0.12	252.7	0.22	60.7	0.91	77.4	0.72
Total FTEs		115.2	746.0	0.15	444.5	0.26	100.2	1.15	147.8	0.78
FTEs per 100 Patient Census (A	Adjusted)	45.0	40.0	4.00	0.5	4.00	40.0	4.40	0.4	4.07
Administrators		15.2	12.3	1.23	9.5	1.60	12.8	1.18	8.1	1.87
Nurses, Licensed		274.3	163.8	1.67	140.0	1.96	213.7	1.28	256.8	1.07
Ancillary Nursing Personnel		13.1	30.0	0.44	12.5	1.05	43.1	0.30	20.5	0.64
All Other Personnel		279.6	318.6	0.88	213.4	1.31 1.55	414.9	0.67	313.3	0.89
Total FTEs		582.1	524.6	1.11	375.4		684.6	0.85	598.7	0.97
Total Hospital:	0.4	Contract with:	Medicare-certified Swing Beds				•	Newborn	•	
Beds Set Up & Staffed	21	Health Maintenance	Yes		verage Beds Use	ea	0	Bassir		0
Discharges	596	Organization (HMO)	)		ischarges		0	Total E		0
Inpatient Days	5,709	Preferred Provider	V	Ir	patient Days		0	Newbo	orn Days	0

Yes

# 194 Children's Wisconsin-Fox Valley Hospital

Neenah, WI 54956

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	5	0	0	0	0.0%	0.0	0.0
Orthopedic	5	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	5	0	0	0	0.0%	0.0	0.0
Hospice	5	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	1	3	322	1,044	95.3%	2.9	3.2
Obstetrics	5	0	0	0	0.0%	0.0	0.0
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	5	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	1	18	274	4,665	71.0%	12.8	17.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	3	0	3.0	Surgical Personnel		0	0	0.0
Physicians & Dentists	6	6	9.5	Radiological Services Personnel		2	1	2.8
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		4	10	8.6
Dental Hygienists	0	0	0.0	Occupational Therapists		3	5	5.8
Registered Nurses	26	47	52.7	Occupational Therapy Assistants/Aides		0	1	0.2
Certified Nurse Midwives	0	0	0.0	Physical Therapists		1	5	4.1
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		0	0	0.0
Ancillary Nursing Personnel	1	6	2.6	Recreational Therapists		1	0	1.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		3	4	6.3
Nurse Practitioners	1	1	1.6	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		1	2	2.2
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		12	5	13.8
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		1	0	1.0
Pharmacy Personnel	0	0	0.0					
Clinical Laboratory Personnel	0	0	0.0		Total	65	93	115.2

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

# 194 Children's Wisconsin-Fox Valley Hospital

Neenah, WI 54956			All GMS Ho	spitals	Analysis Are	a	Volume G	Group	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	3 Value	Ratio	1 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total Gross Pati	ent Revenue									
Medicare	\$6,442	0.0%	48.2%	0.00	49.9%	0.00	44.4%	0.00	0.0%	0.39
Medical Assistance \$1	6,464,606	40.1%	14.2%	2.83	11.2%	3.57	14.1%	2.84	33.7%	1.19
Commercial \$2	3,917,439	58.3%	32.4%	1.80	35.7%	1.63	37.2%	1.57	63.2%	0.92
All Other	\$630,616	1.5%	5.2%	0.29	3.1%	0.49	4.3%	0.36	3.0%	0.51
Deductions as % of Total Gross Patient	Revenue									
Medicare	\$2,077	0.0%	37.1%	0.00	36.8%	0.00	25.2%	0.00	0.0%	0.28
Medical Assistance \$	8,979,844	21.9%	11.2%	1.96	8.8%	2.48	10.0%	2.19	14.5%	1.50
Commercial \$	3,321,308	8.1%	14.9%	0.54	16.3%	0.50	12.1%	0.67	9.1%	0.89
Charity Care	\$48,729	0.1%	0.7%	0.16	0.8%	0.15	0.3%	0.36	0.1%	1.35
Bad Debt	\$329,304	0.8%	0.8%	0.95	0.7%	1.08	0.8%	0.96	1.0%	0.83
All Other	\$692,371	1.7%	3.1%	0.54	1.8%	0.94	3.5%	0.49	1.8%	0.92
Total Deductions \$1	3,373,633	32.6%	67.9%	0.48	65.2%	0.50	51.9%	0.63	26.5%	1.23
Other Revenue & Net Gains or Losses										
Other Revenue as % of Total Revenue		14.7%	6.4%	2.30	2.4%	6.02	3.9%	3.74	15.8%	0.93
Net Gains/Losses as % of Net Income		136.0%	11.1%	12.29	16.2%	8.41	5.4%	25.39	N/A	N/A
Expenses as % of Total Expenses										
Salary/Fringe Benefits \$1	7,739,281	55.0%	41.6%	1.32	38.2%	1.44	47.1%	1.17	56.6%	0.97
Supplies & Services \$1	2,999,482	40.3%	52.7%	0.76	56.2%	0.72	43.9%	0.92	39.2%	1.03
Capital Component \$	1,533,730	4.8%	5.7%	0.83	5.6%	0.84	9.0%	0.53	4.2%	1.13
Fiscal Statistics										
Operating Margin (%)		0.4%	6.4%	0.07	11.1%	0.04	7.7%	0.06	-0.8%	N/A
Total Hospital Net Income (%)		-1.2%	7.1%	N/A	13.0%	N/A	8.1%	N/A	-0.7%	1.87
Return on Equity (%)		-17.1%	3.1%	N/A	9.2%	N/A	8.5%	N/A	-5.5%	3.08
Current Ratio		-1.3	2.9	N/A	27.3	N/A	2.4	N/A	-0.5	2.66
Days in Net Patient Accounts Receivab	le	102.0	85.9	1.19	50.2	2.03	60.0	1.70	73.5	1.39
Average Payment Period		13.8	125.5	0.11	13.9	0.99	45.4	0.30	34.9	0.40
Equity Financing (%)		0.0%	57.8%	N/A	94.3%	N/A	37.9%	N/A	0.0%	0.37
Long-Term Debt to Equity Ratio		0.0	0.4	N/A	0.0	N/A	1.0	N/A	0.0	N/A
Times Interest Earned		0.0	12.0	N/A	761.1	N/A	7.3	N/A	0.0	N/A
Total Asset Turnover		14.0	0.4	32.69	0.7	20.04	1.0	13.37	8.3	1.68
Average Age of Plant (Years)		9.4	19.6	0.48	8.8	1.07	5.6	1.68	7.9	1.19
Increase (Decrease) Total Net Patient F	Revenue	-10.3%	3.9%	N/A	5.6%	N/A	7.6%	N/A	13.9%	N/A
Outpatient Gross Revenue (% of Total (	GPR)	28.4%	67.6%	0.42	71.7%	0.40	83.4%	0.34	36.8%	0.77
Net Revenue Statistics										
Inpatient Net Revenue per Discharge		\$36,208	\$19,469	1.86	\$13,116	2.76	\$20,257	1.79	\$36,786	0.98
Inpatient Net Revenue per Day		\$4,174	\$3,859	1.08	\$3,156	1.32	\$3,306	1.26	\$3,932	1.06
Outpatient Net Revenue per Visit		\$1,505	\$875	1.72	\$911	1.65	\$992	1.52	\$452	3.33
Income Statement		:	As	sets		:	Liabil	lities & Fun	d Balances	
Gross Patient Revenue (GPR)	\$41,019,103	Cash & Ca	sh Equivalents		\$0	Curre	nt Liabilities		\$1	1,208,165
Less Deductions	\$13,373,633		Receivables		\$7,728,347		Term Debt		·	\$0
Net Patient Revenue	\$27,645,470	Other Rece			\$1,996,756		Liabilities		\$1	1,544,632
Plus Other Revenue	\$4,769,629	:					total			2,752,797
Total Revenue	\$32,415,099	Land, Build	lings & Equipmer	nt (Net)	\$1,255,594	:			•	, ,
Less Expenses	\$32,272,492	Other Asse		` '	-\$8,660,347	Unres	stricted Fund Ba	alance	-	\$432,447
Non-Operating Gains/Losses	-\$538,745					Restri	icted Fund Bala	ance		\$0

# 092 ThedaCare Regional Medical Center - Neenah

130 Second Street, PO Box 2021

Neenah, WI 54956 920-729-3100

Control: Other Not-For-Profit

Fiscal Year: 01/01 to 12/31 County: Winnebago Type: GMS Analysis Area: Lake Winnebago (3)

22

1,659

2,974

General Medical & Surgical

Volume Group:

		All GMS Ho	spitals	Analysis 3	Area	Volume G 6	roup	FY 2023 vs.	2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	68.9%	61.5%	1.12	60.2%	1.14	62.5%	1.10	72.6%	0.95
Obstetrics	41.2%	41.1%	1.00	34.1%	0.34	35.5%	1.16	38.9%	1.06
Pediatrics	0.0%	67.0%	N/A	39.5%	N/A	90.3%	N/A	0.0%	N/A
Total Hospital	59.2%	61.6%	0.96	57.4%	1.03	61.3%	0.97	60.5%	0.98
Average Census (Patients)									
Adult Medical-Surgical	48.9	24.9	1.96	23.5	2.08	27.9	1.75	43.6	1.12
Obstetrics	11.5	5.0	2.30	4.7	2.43	4.2	2.75	10.9	1.06
Pediatrics	0.0	1.7	N/A	0.5	N/A	3.6	N/A	0.0	N/A
Total Hospital	94.8	44.9	2.11	34.4	2.75	54.3	1.75	90.2	1.05
Average Length of Stay (Days)									
Adult Medical-Surgical	3.9	4.5	0.86	4.0	0.97	4.4	0.88	4.2	0.93
Obstetrics	2.5	2.4	1.02	2.4	1.05	2.4	1.03	2.5	1.00
Pediatrics	0.0	3.8	N/A	3.3	N/A	3.4	N/A	0.0	N/A
Total Hospital	4.0	4.9	0.83	4.2	0.96	4.7	0.86	4.3	0.93
Surgical Operations									
Inpatient	3,278	989	3.31	966	3.39	1,120	2.93	3,042	1.08
Outpatient	10,730	4,208	2.55	5,983	1.79	5,321	2.02	12,017	0.89
Inpatient as % of All Surgeries	23.4%	19.0%	1.23	13.9%	1.68	17.4%	1.35	20.2%	1.16
Outpatient Visits									
Non-Emergency Visits	91,509	131,799	0.69	87,094	1.05	201,183	0.45	93,729	0.98
Emergency Visits	25,486	16,822	1.52	15,140	1.68	23,507	1.08	24,373	1.05
Full-Time Equivalents (FTEs)									
Administrators	31.0	17.5	1.77	11.2	2.76	18.1	1.71	33.0	0.94
Nurses, Licensed	304.3	232.9	1.31	165.8	1.84	312.2	0.97	322.9	0.94
Ancillary Nursing Personnel	1.4	42.6	0.03	14.8	0.09	44.9	0.03	21.6	0.06
All Other Personnel	491.1	453.0	1.08	252.7	1.94	592.5	0.83	472.1	1.04
Total FTEs	827.8	746.0	1.11	444.5	1.86	967.7	0.86	849.5	0.97
FTEs per 100 Patient Census (Adjusted)									
Administrators	15.8	12.3	1.29	9.5	1.67	9.7	1.62	15.2	1.04
Nurses, Licensed	155.3	163.8	0.95	140.0	1.11	167.7	0.93	148.5	1.05
Ancillary Nursing Personnel	0.7	30.0	0.02	12.5	0.06	24.1	0.03	9.9	0.07
All Other Personnel	250.6	318.6	0.79	213.4	1.17	318.3	0.79	217.1	1.15
Total FTEs	422.4	524.6	0.81	375.4	1.13	519.9	0.81	390.7	1.08

Total Hospital: Medicare-certified Swing Beds: Newborn Nursery: Contract with: Beds Set Up & Staffed Average Beds Used 160 Health Maintenance 0 Bassinets Yes Discharges 8,549 Organization (HMO) Discharges 0 Total Births Inpatient Days 34,584 Inpatient Days 0 Newborn Days Preferred Provider Yes

Organization (PPO)

# 092 ThedaCare Regional Medical Center - Neenah

Neenah, WI 54956

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	71	4,556	17,849	68.9%	48.9	3.9
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	1	12	205	2,425	55.4%	6.6	11.8
Hospice	2	0	127	251	0.0%	0.7	2.0
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	4	0	0	0	0.0%	0.0	0.0
Obstetrics	1	28	1,700	4,207	41.2%	11.5	2.5
Psychiatric	1	19	652	3,122	45.0%	8.6	4.8
Alcoholism/chemical dependency	2	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	2	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	14	242	2,454	48.0%	6.7	10.1
Step-Down (Special Care)	1	16	1,018	4,276	73.2%	11.7	4.2
Neonatal Intensive/Intermediate Care	4	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	3	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	31	0	31.0	Surgical Personnel	27	9	29.6
Physicians & Dentists	0	0	0.0	Radiological Services Personnel	49	35	60.1
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	8	11	11.5
Dental Hygienists	0	0	0.0	Occupational Therapists	11	2	11.2
Registered Nurses	256	98	293.7	Occupational Therapy Assistants/Aides	1	0	1.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists	8	5	10.8
Licensed Practical Nurses	7	8	10.6	Physical Therapy Assistants/Aides	1	1	1.1
Ancillary Nursing Personnel	1	2	1.4	Recreational Therapists	0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists	0	1	0.7
Nurse Practitioners	0	0	0.0	Psychologists	0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers	3	6	5.2
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals	146	91	173.1
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel	101	45	119.4
Pharmacy Personnel	31	4	31.8				
Clinical Laboratory Personnel	28	3	29.6	-	Total 715	321	827.8

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

# 092 ThedaCare Regional Medical Center - Neenah

Neenah, WI 54956			All GMS Ho	spitals	Analysis Are	a	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	3 Value	Ratio	6 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$286,667,660	42.1%	48.2%	0.87	49.9%	0.84	44.9%	0.94	40.6%	1.04
Medical Assistance	\$88,124,419	12.9%	14.2%	0.91	11.2%	1.15	18.0%	0.72	12.5%	1.04
Commercial	\$287,190,036	42.2%	32.4%	1.30	35.7%	1.18	32.5%	1.30	43.6%	0.97
All Other	\$18,927,196	2.8%	5.2%	0.53	3.1%	0.88	4.6%	0.61	3.3%	0.85
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$210,322,896	30.9%	37.1%	0.83	36.8%	0.84	35.8%	0.86	28.4%	1.09
Medical Assistance	\$66,988,929	9.8%	11.2%	0.88	8.8%	1.12	14.0%	0.70	9.6%	1.02
Commercial	\$136,090,014	20.0%	14.9%	1.34	16.3%	1.23	13.9%	1.44	18.7%	1.07
Charity Care	\$5,313,052	0.8%	0.7%	1.07	0.8%	1.01	0.5%	1.46	0.8%	0.94
Bad Debt	\$5,962,258	0.9%	0.8%	1.03	0.7%	1.18	0.8%	1.05	1.3%	0.69
All Other	\$8,968,982	1.3%	3.1%	0.42	1.8%	0.74	2.9%	0.46	1.4%	0.94
Total Deductions	\$433,646,131	63.7%	67.9%	0.94	65.2%	0.98	67.9%	0.94	60.2%	1.06
Other Revenue & Net Gains o	r Losses									
Other Revenue as % of Tota	al Revenue	2.3%	6.4%	0.36	2.4%	0.95	6.1%	0.38	7.6%	0.31
Net Gains/Losses as % of N	let Income	0.0%	11.1%	0.00	16.2%	0.00	10.0%	0.00	0.1%	0.11
Expenses as % of Total Expenses	nses									
Salary/Fringe Benefits	\$91,394,312	39.9%	41.6%	0.96	38.2%	1.05	43.9%	0.91	39.1%	1.02
Supplies & Services	\$122,839,144	53.6%	52.7%	1.02	56.2%	0.95	49.1%	1.09	55.3%	0.97
Capital Component	\$14,757,696	6.4%	5.7%	1.12	5.6%	1.14	6.9%	0.93	5.6%	1.14
Fiscal Statistics										
Operating Margin (%)		9.5%	6.4%	1.50	11.1%	0.86	7.1%	1.34	12.4%	0.77
Total Hospital Net Income (9	%)	9.5%	7.1%	1.34	13.0%	0.74	7.8%	1.22	12.4%	0.77
Return on Equity (%)		5.4%	3.1%	1.76	9.2%	0.58	2.1%	2.57	7.0%	0.77
Current Ratio		49.1	2.9	17.10	27.3	1.80	2.2	22.26	44.4	1.11
Days in Net Patient Account	s Receivable	48.4	85.9	0.56	50.2	0.96	119.9	0.40	48.3	1.00
Average Payment Period		10.2	125.5	0.08	13.9	0.73	229.7	0.04	15.1	0.68
Equity Financing (%)		98.8%	57.8%	1.71	94.3%	1.05	53.3%	1.85	98.2%	1.01
Long-Term Debt to Equity R	atio	0.0	0.4	N/A	0.0	N/A	0.5	N/A	0.0	1.45
Times Interest Earned		0.0	12.0	N/A	761.1	N/A	9.1	N/A	0.0	N/A
Total Asset Turnover		0.6	0.4	1.32	0.7	0.81	0.3	2.12	0.6	1.00
Average Age of Plant (Years	s)	10.0	19.6	0.51	8.8	1.14	25.3	0.40	10.5	0.95
Increase (Decrease) Total N	let Patient Revenue	-0.1%	3.9%	N/A	5.6%	N/A	4.1%	N/A	-3.7%	0.02
Outpatient Gross Revenue (	(% of Total GPR)	55.8%	67.6%	0.83	71.7%	0.78	71.5%	0.78	59.0%	0.95
Net Revenue Statistics										
Inpatient Net Revenue per D	Discharge	\$12,100	\$19,469	0.62	\$13,116	0.92	\$18,306	0.66	\$12,824	0.94
Inpatient Net Revenue per D	Day	\$3,274	\$3,859	0.85	\$3,156	1.04	\$3,976	0.82	\$2,995	1.09
Outpatient Net Revenue per	Visit	\$1,280	\$875	1.46	\$911	1.40	\$752	1.70	\$1,336	0.96
Income State	ement		As	sets		:	Liabili	ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$680,909,311	Cash & Ca	sh Equivalents		\$107,794,234	Curre	nt Liabilities		\$6	3,061,016
Less Deductions	\$433,646,131		Receivables		\$32,754,087	Long-	Term Debt			\$678,546
Net Patient Revenue	\$247,263,180	Other Rece			\$153,001,658		Liabilities			\$0
Plus Other Revenue	\$5,885,697				•		total		\$5	5,382,470
Total Revenue	\$253,148,876	Land, Build	lings & Equipmer	nt (Net)	\$150,320,077	:				
Less Expenses	\$228,991,152	Other Asse		. ,	\$4,242,416	Unres	stricted Fund Ba	lance	\$442	2,730,003
Non-Operating Gains/Losses	\$3,913				•		icted Fund Bala			\$0
Net Income	\$24,161,637	Total Asset	s		\$448,112,472	Total	Liabilities & Fun	d Balance	\$448	3,112,473
	, , , , , , , , , , , , , , , , , , , ,				. , , . –			_	,	, , -

#### 093 Marshfield Medical Center - Neillsville

N3708 River Avenue Neillsville, WI 54456 715-743-3101 Fiscal Year: Type:

Control:

01/01 to 12/31 GMS

Other Not-For-Profit

GMS Critical Access Hospital County: Clark

Analysis Area: West Central (5A)

Volume Group: 2

		All GMS Ho	ospitals	Analysis 5A	Area	Volume G 2	roup	FY 2023 vs.	. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	16.5%	61.5%	0.27	56.8%	0.29	19.5%	0.85	20.3%	0.82
Obstetrics	0.0%	41.1%	N/A	34.7%	N/A	12.6%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	16.5%	61.6%	0.27	54.3%	0.30	19.6%	0.84	20.3%	0.82
Average Census (Patients)									
Adult Medical-Surgical	1.3	24.9	0.05	12.6	0.11	2.6	0.51	1.6	0.82
Obstetrics	0.0	5.0	N/A	2.6	N/A	0.5	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	1.3	44.9	0.03	18.5	0.07	2.9	0.46	1.6	0.82
Average Length of Stay (Days)									
Adult Medical-Surgical	2.3	4.5	0.52	4.3	0.54	3.6	0.65	3.2	0.73
Obstetrics	0.0	2.4	N/A	2.3	N/A	1.8	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	2.3	4.9	0.48	4.4	0.53	3.2	0.73	3.2	0.73
Surgical Operations									
Inpatient	4	989	0.00	358	0.01	169	0.02	16	0.25
Outpatient	223	4,208	0.05	2,715	0.08	1,744	0.13	521	0.43
Inpatient as % of All Surgeries	1.8%	19.0%	0.09	11.6%	0.15	8.9%	0.20	3.0%	0.59
Outpatient Visits									
Non-Emergency Visits	27,659	131,799	0.21	80,185	0.34	28,500	0.97	50,768	0.54
Emergency Visits	3,019	16,822	0.18	8,854	0.34	5,439	0.56	2,999	1.01
Full-Time Equivalents (FTEs)									
Administrators	1.0	17.5	0.06	10.4	0.10	5.9	0.17	1.0	1.00
Nurses, Licensed	35.7	232.9	0.15	132.4	0.27	39.4	0.91	44.7	0.80
Ancillary Nursing Personnel	8.4	42.6	0.20	20.9	0.40	6.0	1.40	9.7	0.87
All Other Personnel	96.5	453.0	0.21	273.9	0.35	78.1	1.24	95.2	1.01
Total FTEs	141.6	746.0	0.19	437.6	0.32	129.4	1.09	150.5	0.94
FTEs per 100 Patient Census (Adjusted)									
Administrators	4.8	12.3	0.39	13.2	0.37	29.9	0.16	4.5	1.08
Nurses, Licensed	172.5	163.8	1.05	167.9	1.03	199.9	0.86	199.3	0.87
Ancillary Nursing Personnel	40.6	30.0	1.35	26.5	1.53	30.4	1.33	43.0	0.94
All Other Personnel	465.7	318.6	1.46	347.5	1.34	396.6	1.17	424.4	1.10
Total FTEs	683.7	524.6	1.30	555.1	1.23	656.8	1.04	671.2	1.02
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	Nursery:	

Beds Set Up & Staffed 8
Discharges 206
Inpatient Days 483

ontract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

Yes Yes Medicare-certified Swing Beds:Average Beds Used2Discharges35Inpatient Days588

Newborn Nursery:
2 Bassinets
35 Total Births
588 Newborn Days

0

0

0

#### 093 Marshfield Medical Center - Neillsville

Neillsville, WI 54456

•		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	8	206	483	16.5%	1.3	2.3
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	3	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	3	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0
Burn Care	3	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5_	0	0_	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	1	0	1.0	Surgical Personnel		1	0	1.0
Physicians & Dentists	5	2	5.0	Radiological Services Personnel		6	1	6.0
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		2	3	2.9
Dental Hygienists	0	0	0.0	Occupational Therapists		0	2	1.0
Registered Nurses	30	11	33.9	Occupational Therapy Assistants/Aides		0	1	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		3	1	3.6
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		1	1	1.0
Ancillary Nursing Personnel	6	7	8.4	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	1	0	1.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	2	8.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		23	3	24.6
Health Info Mgmt-Administrators/Technicians	1	0	1.0	All Other Personnel		37	14	41.5
Pharmacy Personnel	1	0	1.0					
Clinical Laboratory Personnel	7	0	7.0		Total	126	48	141.6

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

## 093 Marshfield Medical Center - Neillsville

Neillsville, WI 54456	- Nomovine		All GMS Hos	spitals	Analysis Are	ea	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	5A Value	Ratio	2 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue								-	
Medicare	\$26,609,353	51.4%	48.2%	1.07	51.7%	0.99	47.8%	1.08	47.9%	1.07
Medical Assistance	\$6,836,967	13.2%	14.2%	0.93	12.2%	1.08	12.9%	1.03	13.1%	1.01
Commercial	\$15,447,102	29.8%	32.4%	0.92	31.5%	0.95	35.2%	0.85	31.8%	0.94
All Other	\$2,904,392	5.6%	5.2%	1.07	4.7%	1.20	4.2%	1.33	7.3%	0.77
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$13,654,813	26.4%	37.1%	0.71	34.8%	0.76	28.9%	0.91	26.1%	1.01
Medical Assistance	\$4,218,311	8.1%	11.2%	0.73	8.8%	0.92	8.0%	1.01	9.3%	0.87
Commercial	\$4,304,295	8.3%	14.9%	0.56	10.5%	0.79	13.7%	0.61	11.4%	0.73
Charity Care	-\$220,448	-0.4%	0.7%	N/A	0.4%	N/A	0.6%	N/A	0.8%	N/A
Bad Debt	\$1,103,061	2.1%	0.8%	2.51	1.1%	1.86	0.8%	2.58	1.4%	1.54
All Other	\$1,241,007	2.4%	3.1%	0.77	3.0%	0.79	5.2%	0.46	4.3%	0.56
Total Deductions	\$24,301,039	46.9%	67.9%	0.69	58.7%	0.80	57.3%	0.82	53.3%	0.88
Other Revenue & Net Gains o	r Losses									
Other Revenue as % of Tota	l Revenue	3.4%	6.4%	0.53	4.2%	0.81	2.9%	1.15	3.4%	1.00
Net Gains/Losses as % of N		0.0%	11.1%	N/A	33.8%	N/A	7.9%	N/A	0.0%	N/A
Expenses as % of Total Exper										
Salary/Fringe Benefits	\$13,429,990	46.1%	41.6%	1.11	48.8%	0.94	41.9%	1.10	46.6%	0.99
Supplies & Services	\$13,946,386	47.9%	52.7%	0.91	46.5%	1.03	51.7%	0.93	46.3%	1.03
Capital Component	\$1,756,875	6.0%	5.7%	1.05	4.7%	1.29	6.4%	0.94	7.1%	0.85
Fiscal Statistics										
Operating Margin (%)		-2.4%	6.4%	N/A	4.9%	N/A	12.9%	N/A	-17.3%	0.14
Total Hospital Net Income (%	%)	-2.4%	7.1%	N/A	7.2%	N/A	13.9%	N/A	-17.3%	0.14
Return on Equity (%)		0.0%	3.1%	N/A	1.3%	N/A	1.2%	N/A	-0.2%	0.15
Current Ratio		0.9	2.9	0.31	1.1	0.79	1.0	0.90	1.5	0.59
Days in Net Patient Account	s Receivable	3,592.4	85.9	41.81	210.1	17.10	442.3	8.12	4,675.1	0.77
Average Payment Period		9,016.4	125.5	71.84	460.7	19.57	1183.6	7.62	5,039.9	1.79
Equity Financing (%)		31.3%	57.8%	0.54	38.6%	0.81	33.2%	0.94	37.8%	0.83
Long-Term Debt to Equity Ra	atio	1.3	0.4	3.31	0.9	1.42	1.2	1.12	1.2	1.09
Times Interest Earned		-233.5	12.0	N/A	22.9	N/A	46.5	N/A	-16,734.6	0.01
Total Asset Turnover		0.0	0.4	0.02	0.2	0.06	0.1	0.12	0.0	1.13
Average Age of Plant (Years		561.6	19.6	28.70	56.0	10.02	99.6	5.64	428.8	1.31
Increase (Decrease) Total N		6.5%	3.9%	1.64	7.4%	0.87	20.1%	0.32	-31.0%	N/A
Outpatient Gross Revenue (	% of Total GPR)	93.5%	67.6%	1.38	76.6%	1.22	85.5%	1.09	92.4%	1.01
Net Revenue Statistics										
Inpatient Net Revenue per D		\$7,021	\$19,469	0.36	\$17,024	0.41	\$16,973	0.41	\$15,873	0.44
Inpatient Net Revenue per D	=	\$1,531	\$3,859	0.40	\$3,633	0.42	\$3,576	0.43	\$2,596	0.59
Outpatient Net Revenue per	Visit	\$876	\$875	1.00	\$979	0.90	\$948	0.92	\$433	2.02
Income State				sets		:		ities & Fun	d Balances	
Gross Patient Revenue (GPR)	\$51,797,814		sh Equivalents		-\$12,808,371	Curre	nt Liabilities			5,370,414
Less Deductions	\$24,301,039		Receivables		\$270,627,028		Term Debt			2,290,701
Net Patient Revenue	\$27,496,775	Other Rece	ivables		\$219,577,908		Liabilities			,289,257
Plus Other Revenue	\$960,679				<b>.</b>	Sub	total		\$1,979	9,950,372
Total Revenue	\$28,457,454		ings & Equipmen	nt (Net)	\$1,113,004,986					
Less Expenses	\$29,133,251	Other Asse	ts		\$1,293,275,930		stricted Fund Ba			3,727,111
Non-Operating Gains/Losses	\$0						icted Fund Bala			5,027,856
Net Income	-\$675,797	Total Asset	3		\$2,883,677,481	Total	Liabilities & Fun	id Balance	\$2,883	3,677,483

# 325 Froedtert Community Hospital - New Berlin

4805 S Moorland New Berlin, WI 53151 262-796-0001

Fiscal Year: Type:

07/01 to 06/30 GMS

General Medical & Surgical

County: Analysis Area:

Waukesha Southeastern (2A)

Volume Group: 2

Control:	Other Not-For-Profit
Contion.	

		All GMS Ho	ospitals	Analysis <i>i</i> 2A	Area	Volume G	roup	FY 2023 vs	s. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	- Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	22.6%	61.5%	0.37	63.8%	0.35	19.5%	1.16	14.3%	1.58
Obstetrics	0.0%	41.1%	N/A	44.7%	N/A	12.6%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	22.6%	61.6%	0.37	63.4%	0.36	19.6%	1.15	14.3%	1.58
Average Census (Patients)									
Adult Medical-Surgical	0.9	24.9	0.04	22.9	0.04	2.6	0.35	1.1	0.79
Obstetrics	0.0	5.0	N/A	5.1	N/A	0.5	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	0.9	44.9	0.02	42.7	0.02	2.9	0.31	1.1	0.79
Average Length of Stay (Days)									
Adult Medical-Surgical	2.1	4.5	0.47	4.3	0.49	3.6	0.59	2.5	0.86
Obstetrics	0.0	2.4	N/A	2.3	N/A	1.8	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	2.1	4.9	0.44	4.5	0.48	3.2	0.66	2.5	0.86
Surgical Operations									
Inpatient	0	989	N/A	1,038	N/A	169	N/A	0	N/A
Outpatient	0	4,208	N/A	4,019	N/A	1,744	N/A	0	N/A
Inpatient as % of All Surgeries	0.0%	19.0%	N/A	20.5%	N/A	8.9%	N/A	0.0%	N/A
Outpatient Visits									
Non-Emergency Visits	75	131,799	0.00	117,094	0.00	28,500	0.00	52	1.44
Emergency Visits	11,733	16,822	0.70	18,746	0.63	5,439	2.16	11,099	1.06
Full-Time Equivalents (FTEs)					0.07				
Administrators	1.0	17.5	0.06	14.2	0.07	5.9	0.17	3.0	0.33
Nurses, Licensed	15.1	232.9	0.06	188.0	0.08	39.4	0.38	23.7	0.64
Ancillary Nursing Personnel	0.0	42.6	N/A	37.4	N/A	6.0	N/A	0.3	0.00
All Other Personnel	11.0	453.0	0.02	333.2	0.03	78.1	0.14	27.8	0.39
Total FTEs	27.1	746.0	0.04	572.8	0.05	129.4	0.21	54.8	0.49
FTEs per 100 Patient Census (Adjus	ted)	40.0	0.40	40.4	0.50	00.0	0.00	40.7	0.00
Administrators	5.9	12.3	0.48	10.1	0.58	29.9	0.20	19.7	0.30
Nurses, Licensed	88.9	163.8	0.54	134.3	0.66	199.9	0.44	155.3	0.57
Ancillary Nursing Personnel	0.0	30.0	N/A	26.7	N/A	30.4	N/A	2.1	0.00
All Other Personnel	64.4	318.6	0.20	238.0	0.27	396.6	0.16	182.2	0.35
Total FTEs	159.2	524.6	0.30	409.2	0.39	656.8	0.24	359.2	0.44
Total Hospital:	Contract with:						Newborn	_	•
•	4 Health Maintenance	V		verage Beds Us	ed	0	Bassin		0
Discharges 154		J) 103		ischarges		0	Total E		0
Inpatient Days 330	O Preferred Provider	V	Ir	npatient Days		0	Newbo	orn Days	0
		. Yes							

Yes

Organization (PPO)

# 325 Froedtert Community Hospital - New Berlin

New Berlin, WI 53151

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	4	154	330	22.6%	0.9	2.1
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	3	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	3	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	3	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	3_	0	0_	0_	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	1	0	1.0	Surgical Personnel		0	0	0.0
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		0	0	0.0
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		0	0	0.0
Dental Hygienists	0	0	0.0	Occupational Therapists		0	0	0.0
Registered Nurses	8	14	15.1	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		0	0	0.0
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		0	0	0.0
Ancillary Nursing Personnel	0	0	0.0	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		3	4	4.2
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		3	4	5.7
Pharmacy Personnel	0	0	0.0					
Clinical Laboratory Personnel	1	0	1.0		Total	16	22	27.1

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 325 Froedtert Community Hospital - New Berlin

New Berlin, WI 53151			All GMS Ho	spitals	Analysis Are	ea	Volume G	roup	FY 2023 v	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	2A Value	Ratio	2 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total G	Fross Patient Revenue									
Medicare	\$16,610,743	38.6%	48.2%	0.80	53.0%	0.73	47.8%	0.81	36.8%	1.05
Medical Assistance	\$6,780,463	15.7%	14.2%	1.11	11.4%	1.39	12.9%	1.22	14.3%	1.10
Commercial	\$18,586,290	43.2%	32.4%	1.33	32.8%	1.31	35.2%	1.23	45.8%	0.94
All Other	\$1,079,146	2.5%	5.2%	0.48	2.8%	0.90	4.2%	0.60	3.1%	0.81
Deductions as % of Total Gross	s Patient Revenue									
Medicare	\$13,914,002	32.3%	37.1%	0.87	43.5%	0.74	28.9%	1.12	30.1%	1.07
Medical Assistance	\$6,154,143	14.3%	11.2%	1.28	9.4%	1.53	8.0%	1.78	13.4%	1.06
Commercial	\$9,501,057	22.1%	14.9%	1.48	15.9%	1.39	13.7%	1.61	21.5%	1.02
Charity Care	\$150,717	0.4%	0.7%	0.48	0.8%	0.43	0.6%	0.62	1.1%	0.33
Bad Debt	\$843,997	2.0%	0.8%	2.31	0.9%	2.19	0.8%	2.38	5.0%	0.39
All Other	\$522,371	1.2%	3.1%	0.39	1.8%	0.69	5.2%	0.23	2.3%	0.52
Total Deductions	\$31,086,287	72.2%	67.9%	1.06	72.2%	1.00	57.3%	1.26	73.5%	0.98
Other Revenue & Net Gains or										
Other Revenue as % of Total		0.0%	6.4%	0.00	4.3%	0.00	2.9%	0.00	0.0%	1.86
Net Gains/Losses as % of Ne		0.0%	11.1%	N/A	N/A	N/A	7.9%	N/A	0.0%	N/A
Expenses as % of Total Expens										
Salary/Fringe Benefits	\$3,836,838	50.6%	41.6%	1.22	38.8%	1.31	41.9%	1.21	47.7%	1.06
Supplies & Services	\$2,643,613	34.9%	52.7%	0.66	53.3%	0.65	51.7%	0.67	40.8%	0.85
Capital Component	\$1,101,225	14.5%	5.7%	2.53	7.9%	1.83	6.4%	2.26	11.4%	1.27
Fiscal Statistics						! ! ! ! !				
Operating Margin (%)		36.7%	6.4%	5.76	9.2%	4.00	12.9%	2.84	9.7%	3.77
Total Hospital Net Income (%)	)	36.7%	7.1%	5.16	8.1%	4.51	13.9%	2.65	9.7%	3.77
Return on Equity (%)	,	109.4%	3.1%	35.77	4.9%	22.32	1.2%	93.43	18.3%	5.99
Current Ratio		8.4	2.9	2.92	12.4	0.68	1.0	8.44	6.0	1.39
Days in Net Patient Accounts	Receivable	64.7	85.9	0.75	50.4	1.28	442.3	0.15	113.3	0.57
Average Payment Period		12.4	125.5	0.10	31.3	0.39	1183.6	0.01	21.6	0.57
Equity Financing (%)		93.8%	57.8%	1.62	85.9%	1.09	33.2%	2.82	90.2%	1.04
Long-Term Debt to Equity Rat	tio	0.0	0.4	N/A	0.1	N/A	1.2	N/A	0.0	N/A
Times Interest Earned		0.0	12.0	N/A	8.8	N/A	46.5	N/A	0.0	N/A
Total Asset Turnover		3.0	0.4	6.98	0.6	4.89	0.1	35.69	1.9	1.59
Average Age of Plant (Years)		5.9	19.6	0.30	11.9	0.50	99.6	0.06	4.6	1.30
Increase (Decrease) Total Ne		3.9%	3.9%	0.99	0.8%	4.67	20.1%	0.19	0.0%	N/A
Outpatient Gross Revenue (%		94.5%	67.6%	1.40	68.7%	1.37	85.5%	1.11	92.2%	1.02
Net Revenue Statistics	1. T F . T T. 1									
Inpatient Net Revenue per Dis	scharge	\$8,474	\$19,469	0.44	\$14,690	0.58	\$16,973	0.50	\$9,368	0.90
Inpatient Net Revenue per Da		\$3,816	\$3,859	0.99	\$3,206	1.19	\$3,576	1.07	\$3,621	1.05
Outpatient Net Revenue per \		\$975	\$875	1.11	\$746	1.31	\$948	1.03	\$913	1.07
Income Stater		;		sets	ψσ	:	•		d Balances	
Gross Patient Revenue (GPR)	\$43,056,642	Cash & Ca	sh Equivalents	55615	\$0	Curre	ent Liabilities	ities & i uii	u Dalalices	\$248,387
Less Deductions	\$31,086,287		Receivables		\$2,120,861		-Term Debt			\$0
Net Patient Revenue	\$11,970,355	Other Rece			\$8,827	, –	Liabilities			\$0 \$0
Plus Other Revenue	\$1,321	Culei Nece	ervables		ψ0,021		ototal			\$248,387
Total Revenue	\$1,321 \$11,971,676	Land Ruild	lings & Equipmer	nt (Net)	\$1,926,679	Sur	notal .			ψ <b>∠+</b> 0,307
Less Expenses	\$7,581,676	Other Asse	•	it (INCt)	-\$45,130	Linro	stricted Fund Ba	lance	<b>c</b>	3,762,850
Non-Operating Gains/Losses	\$7,501,676	Cuici Asse			-φ <del>4</del> υ, 130		icted Fund Bala		Φ	\$0
Net Income	\$4,390,000	Total Asset	c		\$4,011,237		Liabilities & Fur		¢	ە 4,011,237
INCL HICOINE	\$ <del>4</del> ,390,000	Total Asset	5		Φ <del>4</del> ,U11,237	iolal	LIADIIILIES & FUI	iu Daiaiice	<b>Þ</b>	4,011,237

# 094 ThedaCare Medical Center - New London

1405 Mill Street, PO Box 307 New London, WI 54961

920-982-5330

Fiscal Year:

Control:

Type: GMS

Critical Access Hospital Other Not-For-Profit

01/01 to 12/31

County: Analysis Area:

Outagamie Lake Winnebago (3)

Volume Group:

		All GMS Ho	ospitals	Analysis	Area	Volume Group		FY 2023 vs.	. 2022
				3		3			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	16.2%	61.5%	0.26	60.2%	0.27	32.8%	0.49	14.6%	1.11
Obstetrics	0.0%	41.1%	N/A	34.1%	N/A	18.9%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	39.5%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	16.7%	61.6%	0.27	57.4%	0.29	35.7%	0.47	16.3%	1.02
Average Census (Patients)									
Adult Medical-Surgical	4.0	24.9	0.16	23.5	0.17	5.6	0.72	3.6	1.11
Obstetrics	0.0	5.0	N/A	4.7	N/A	0.8	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	0.5	N/A	0.0	N/A	0.0	N/A
Total Hospital	4.2	44.9	0.09	34.4	0.12	8.1	0.52	4.1	1.02
Average Length of Stay (Days)									
Adult Medical-Surgical	2.8	4.5	0.61	4.0	0.68	3.8	0.73	3.1	0.88
Obstetrics	0.0	2.4	N/A	2.4	N/A	2.1	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	3.3	N/A	0.0	N/A	0.0	N/A
Total Hospital	2.8	4.9	0.57	4.2	0.66	3.8	0.72	3.3	0.83
Surgical Operations									
Inpatient	40	989	0.04	966	0.04	135	0.30	46	0.87
Outpatient	2,263	4,208	0.54	5,983	0.38	1,616	1.40	2,107	1.07
Inpatient as % of All Surgeries	1.7%	19.0%	0.09	13.9%	0.12	7.7%	0.23	2.1%	0.81
Outpatient Visits									
Non-Emergency Visits	46,455	131,799	0.35	87,094	0.53	55,406	0.84	48,312	0.96
Emergency Visits	9,193	16,822	0.55	15,140	0.61	8,784	1.05	8,921	1.03
Full-Time Equivalents (FTEs)									
Administrators	7.0	17.5	0.40	11.2	0.62	10.8	0.65	5.0	1.40
Nurses, Licensed	35.1	232.9	0.15	165.8	0.21	65.3	0.54	42.6	0.82
Ancillary Nursing Personnel	0.0	42.6	N/A	14.8	N/A	8.4	N/A	0.0	N/A
All Other Personnel	89.7	453.0	0.20	252.7	0.35	151.7	0.59	95.9	0.94
Total FTEs	131.8	746.0	0.18	444.5	0.30	236.3	0.56	143.5	0.92
FTEs per 100 Patient Census (Adjusted)									
Administrators	19.8	12.3	1.61	9.5	2.09	21.5	0.92	12.4	1.60
Nurses, Licensed	99.2	163.8	0.61	140.0	0.71	129.7	0.76	105.3	0.94
Ancillary Nursing Personnel	0.0	30.0	N/A	12.5	N/A	16.8	N/A	0.0	N/A
All Other Personnel	253.4	318.6	0.80	213.4	1.19	301.4	0.84	237.2	1.07
Total FTEs	372.3	524.6	0.71	375.4	0.99	469.3	0.79	354.9	1.05
Total Hospital:	Contract with:	-	Medi	care-certified S	wing Beds:		Newborn	Nurserv:	

Total Hospital:		Contract with:		Medicare-certified Swing Beds:	1	Newborn Nursery:	
Beds Set Up & Staffed	25	Health Maintenance	.,	Average Beds Used	3	Bassinets	0
Discharges	553	Organization (HMO)	Yes	Discharges	67	Total Births	0
Inpatient Days	1,523	Preferred Provider Organization (PPO)	Yes	Inpatient Days	1,026	Newborn Days	0

## 094 ThedaCare Medical Center - New London

New London, WI 54961

,		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care ´	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	25	536	1,478	16.2%	4.0	2.8
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	2	0	12	45	0.0%	0.1	3.8
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	3	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0
Burn Care	4	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	7	0	7.0	Surgical Personnel		3	1	3.5
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		7	5	9.2
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		2	1	2.1
Dental Hygienists	0	0	0.0	Occupational Therapists		1	1	1.1
Registered Nurses	30	12	34.5	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		2	1	2.1
Licensed Practical Nurses	0	1	0.6	Physical Therapy Assistants/Aides		1	1	1.1
Ancillary Nursing Personnel	0	0	0.0	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		15	16	19.8
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		32	14	38.2
Pharmacy Personnel	3	1	3.1					
Clinical Laboratory Personnel	8	0	8.0		Total	111	57	131.8

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

## 094 ThedaCare Medical Center - New London

New London, WI 54961			All GMS Ho	ospitals	Analysis Are	ea	Volume G	Group	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	3 Value	Ratio	3 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total C	Gross Patient Revenue									
Medicare	\$45,640,092	48.4%	48.2%	1.00	49.9%	0.97	50.4%	0.96	49.7%	0.97
Medical Assistance	\$10,537,102	11.2%	14.2%	0.79	11.2%	0.99	11.9%	0.94	10.6%	1.06
Commercial	\$36,397,124	38.6%	32.4%	1.19	35.7%	1.08	34.9%	1.10	38.0%	1.01
All Other	\$1,803,210	1.9%	5.2%	0.37	3.1%	0.61	2.7%	0.70	1.7%	1.11
Deductions as % of Total Gros	s Patient Revenue									
Medicare	\$30,634,576	32.5%	37.1%	0.88	36.8%	0.88	34.8%	0.93	32.0%	1.01
Medical Assistance	\$8,590,352	9.1%	11.2%	0.81	8.8%	1.03	8.4%	1.08	8.3%	1.10
Commercial	\$13,750,809	14.6%	14.9%	0.98	16.3%	0.89	13.4%	1.09	13.6%	1.07
Charity Care	\$835,915	0.9%	0.7%	1.21	0.8%	1.14	0.7%	1.28	0.9%	1.04
Bad Debt	\$1,713,993	1.8%	0.8%	2.14	0.7%	2.45	1.0%	1.89	2.4%	0.77
All Other	\$681,251	0.7%	3.1%	0.23	1.8%	0.40	1.9%	0.39	0.6%	1.17
Total Deductions	\$56,206,896	59.6%	67.9%	0.88	65.2%	0.91	60.1%	0.99	57.8%	1.03
Other Revenue & Net Gains or	Losses									
Other Revenue as % of Total	Revenue	1.1%	6.4%	0.18	2.4%	0.46	3.7%	0.31	3.5%	0.32
Net Gains/Losses as % of Ne	et Income	N/A	11.1%	N/A	16.2%	N/A	21.8%	N/A	N/A	N/A
Expenses as % of Total Expense	ses									
Salary/Fringe Benefits	\$17,926,268	53.2%	41.6%	1.28	38.2%	1.39	46.1%	1.15	49.2%	1.08
Supplies & Services	\$13,882,518	41.2%	52.7%	0.78	56.2%	0.73	46.6%	0.88	45.5%	0.90
Capital Component	\$1,916,853	5.7%	5.7%	0.99	5.6%	1.01	7.3%	0.78	5.3%	1.08
Fiscal Statistics										
Operating Margin (%)		12.6%	6.4%	1.98	11.1%	1.14	8.5%	1.48	12.4%	1.02
Total Hospital Net Income (%	o)	12.5%	7.1%	1.76	13.0%	0.96	10.7%	1.17	12.4%	1.01
Return on Equity (%)		10.7%	3.1%	3.50	9.2%	1.16	2.9%	3.72	15.3%	0.70
Current Ratio		524.2	2.9	182.49	27.3	19.18	1.7	304.55	-54.2	N/A
Days in Net Patient Accounts	Receivable	42.6	85.9	0.50	50.2	0.85	136.5	0.31	47.9	0.89
Average Payment Period		0.7	125.5	0.01	13.9	0.05	286.0	0.00	-3.4	N/A
Equity Financing (%)		100.0%	57.8%	1.73	94.3%	1.06	49.5%	2.02	101.2%	0.99
Long-Term Debt to Equity Ra	tio	0.0	0.4	N/A	0.0	N/A	0.6	N/A	0.0	0.71
Times Interest Earned		0.0	12.0	N/A	761.1	N/A	15.7	N/A	0.0	N/A
Total Asset Turnover		0.9	0.4	2.01	0.7	1.23	0.3	3.25	1.2	0.69
Average Age of Plant (Years)		13.8	19.6	0.71	8.8	1.57	26.1	0.53	13.5	1.02
Increase (Decrease) Total Ne		1.6%	3.9%	0.40	5.6%	0.28	9.7%	0.16	2.2%	0.72
Outpatient Gross Revenue (%	% of Total GPR)	88.2%	67.6%	1.31	71.7%	1.23	84.3%	1.05	90.0%	0.98
Net Revenue Statistics										
Inpatient Net Revenue per Di		\$6,274	\$19,469	0.32	\$13,116	0.48	\$14,823	0.42	\$6,260	1.00
Inpatient Net Revenue per Da	ay	\$1,314	\$3,859	0.34	\$3,156	0.42	\$3,524	0.37	\$1,166	1.13
Outpatient Net Revenue per '	Visit	\$645	\$875	0.74	\$911	0.71	\$832	0.77	\$633	1.02
Income State	ment		A	ssets		•	Liabi	lities & Fun	d Balances	
Gross Patient Revenue (GPR)	\$94,377,528	Cash & Ca	sh Equivalents		\$24,634,165	Curre	nt Liabilities			\$58,252
Less Deductions	\$56,206,896		Receivables		\$4,456,768	Long-	Term Debt			-\$67,650
Net Patient Revenue	\$38,170,632	Other Rece	eivables		\$0		Liabilities			\$0
Plus Other Revenue	\$433,283			·		total			-\$9,398	
Total Revenue	\$38,603,914	Land, Build	lings & Equipme	nt (Net)	\$14,511,867	:				
Less Expenses	\$33,725,639	Other Asse		. ,	\$1,446,574	Unres	stricted Fund B	alance	\$45	5,058,773
Non-Operating Gains/Losses	-\$55,323	:			. , ,		icted Fund Bala		,	\$0
Net Income	\$4,822,952	Total Asset	S		\$45,049,374		Liabilities & Fu		\$45	5,049,375
	Ţ.,5 <u></u> ,50 <u>_</u>				Ţ , <b>0</b> . <b>0</b> , <b>0</b> !				Ψ 10	.,,

#### 095 Westfields Hospital & Clinic

535 Hospital Road New Richmond, WI 54017

715-243-2600

Fiscal Year: Type:

Control:

01/01 to 12/31

GMS
Critical Access Hospital

County: Analysis Area: Saint Croix West Central (5A)

Volume Group: 4

Cittical Access Hospital	VOIC
Other Not-For-Profit	

		All GMS Hospitals Analysis Area 5A		Volume G 4	roup	FY 2023 vs	. 2022		
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	45.8%	61.5%	0.75	56.8%	0.81	42.9%	1.07	44.4%	1.03
Obstetrics	9.7%	41.1%	0.24	34.7%	0.02	20.5%	0.47	8.5%	1.15
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	35.3%	61.6%	0.57	54.3%	0.65	39.2%	0.90	33.9%	1.04
Average Census (Patients)									
Adult Medical-Surgical	7.8	24.9	0.31	12.6	0.62	9.2	0.84	7.5	1.03
Obstetrics	0.7	5.0	0.14	2.6	0.26	1.1	0.61	0.6	1.15
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	8.5	44.9	0.19	18.5	0.46	12.6	0.67	8.1	1.04
Average Length of Stay (Days)									
Adult Medical-Surgical	3.4	4.5	0.76	4.3	0.80	3.7	0.92	3.4	1.01
Obstetrics	2.1	2.4	0.86	2.3	0.92	2.0	1.03	1.9	1.13
Pediatrics	0.0	3.8	N/A	0.0	N/A	2.0	N/A	0.0	N/A
Total Hospital	3.3	4.9	0.68	4.4	0.74	3.8	0.87	3.2	1.01
Surgical Operations									
Inpatient	172	989	0.17	358	0.48	224	0.77	133	1.29
Outpatient	2,634	4,208	0.63	2,715	0.97	2,033	1.30	2,457	1.07
Inpatient as % of All Surgeries	6.1%	19.0%	0.32	11.6%	0.53	9.9%	0.62	5.1%	1.19
Outpatient Visits									
Non-Emergency Visits	109,190	131,799	0.83	80,185	1.36	77,115	1.42	109,121	1.00
Emergency Visits	9,301	16,822	0.55	8,854	1.05	11,550	0.81	9,487	0.98
Full-Time Equivalents (FTEs)									
Administrators	8.2	17.5	0.47	10.4	0.79	10.6	0.78	9.0	0.91
Nurses, Licensed	84.3	232.9	0.36	132.4	0.64	97.4	0.87	87.1	0.97
Ancillary Nursing Personnel	17.5	42.6	0.41	20.9	0.84	15.0	1.17	27.8	0.63
All Other Personnel	189.8	453.0	0.42	273.9	0.69	210.0	0.90	211.9	0.90
Total FTEs	299.8	746.0	0.40	437.6	0.69	333.0	0.90	335.7	0.89
FTEs per 100 Patient Census (Adjusted)									
Administrators	10.6	12.3	0.86	13.2	0.80	15.0	0.70	12.4	0.85
Nurses, Licensed	108.4	163.8	0.66	167.9	0.65	138.1	0.79	119.9	0.90
Ancillary Nursing Personnel	22.5	30.0	0.75	26.5	0.85	21.2	1.06	38.2	0.59
All Other Personnel	244.1	318.6	0.77	347.5	0.70	297.9	0.82	291.8	0.84
Total FTEs	385.6	524.6	0.73	555.1	0.69	472.2	0.82	462.3	0.83
Total Hospital:	Contract with:		Medicare-certified Swing Beds: Newborn Nurs				Nursery:		
Beds Set Up & Staffed 24	Health Maintenance	Vec	Α	verage Beds Us	ed	2	Bassir	nets	1

Beds Set Up & Staffed 24
Discharges 943
Inpatient Days 3,091

ontract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

Yes

Yes

edicare-certified Swing Beds Average Beds Used Discharges Inpatient Days 2 Bi 27 To 393 N

Bassinets 1
Total Births 99
Newborn Days 191

# **095 Westfields Hospital & Clinic** New Richmond, WI 54017

, , ,		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	17	824	2,842	45.8%	7.8	3.4
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	2	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	7	119	249	9.7%	0.7	2.1
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0		0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	3	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	3	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	3	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	6	3	8.2	Surgical Personnel		2	1	2.0
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		8	1	8.3
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		2	5	4.3
Dental Hygienists	0	0	0.0	Occupational Therapists		2	6	4.0
Registered Nurses	24	95	76.5	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		3	7	7.4
Licensed Practical Nurses	3	5	5.5	Physical Therapy Assistants/Aides		1	1	1.5
Ancillary Nursing Personnel	8	24	17.5	Recreational Therapists		0	0	0.0
Physician Assistants	0	5	3.3	Dietitians & Nutritionists		0	1	0.5
Nurse Practitioners	1	2	2.4	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	1	8.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		18	15	27.1
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		69	32	84.9
Pharmacy Personnel	8	17	17.1					
Clinical Laboratory Personnel	11	6	13.5		Total	176	237	299.8

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

# 095 Westfields Hospital & Clinic

New Richmond, WI 54017			All GMS Hos	spitals	Analysis Are	ea	Volume Gr	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	5A Value	Ratio	4 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$82,246,008	44.3%	48.2%	0.92	51.7%	0.86	47.9%	0.92	43.4%	1.02
Medical Assistance	\$20,379,588	11.0%	14.2%	0.77	12.2%	0.90	13.8%	0.79	10.8%	1.02
Commercial	\$76,724,100	41.3%	32.4%	1.28	31.5%	1.31	33.5%	1.23	42.5%	0.97
All Other	\$6,441,895	3.5%	5.2%	0.66	4.7%	0.74	4.8%	0.73	3.2%	1.07
Deductions as % of Total Gros	ss Patient Revenue									
Medicare	\$43,381,687	23.3%	37.1%	0.63	34.8%	0.67	33.7%	0.69	22.3%	1.04
Medical Assistance	\$12,426,374	6.7%	11.2%	0.60	8.8%	0.76	10.5%	0.64	7.1%	0.94
Commercial	\$28,577,780	15.4%	14.9%	1.03	10.5%	1.47	14.1%	1.09	15.7%	0.98
Charity Care	\$1,015,950	0.5%	0.7%	0.75	0.4%	1.45	0.6%	0.89	0.4%	1.55
Bad Debt	\$3,343,449	1.8%	0.8%	2.12	1.1%	1.58	1.0%	1.74	1.1%	1.68
All Other	\$4,082,684	2.2%	3.1%	0.70	3.0%	0.72	2.9%	0.75	1.9%	1.17
Total Deductions	\$92,827,922	50.0%	67.9%	0.74	58.7%	0.85	62.8%	0.80	48.5%	1.03
Other Revenue & Net Gains or	r Losses									
Other Revenue as % of Tota	l Revenue	0.8%	6.4%	0.13	4.2%	0.19	6.2%	0.13	1.4%	0.58
Net Gains/Losses as % of No	et Income	45.4%	11.1%	4.10	33.8%	1.34	28.7%	1.58	N/A	N/A
Expenses as % of Total Expen	ises									
Salary/Fringe Benefits	\$36,417,754	40.7%	41.6%	0.98	48.8%	0.83	47.2%	0.86	37.8%	1.08
Supplies & Services	\$49,384,474	55.2%	52.7%	1.05	46.5%	1.19	46.1%	1.20	57.9%	0.95
Capital Component	\$3,661,027	4.1%	5.7%	0.71	4.7%	0.87	6.7%	0.61	4.3%	0.94
Fiscal Statistics										
Operating Margin (%)		4.5%	6.4%	0.71	4.9%	0.93	6.7%	0.68	7.1%	0.64
Total Hospital Net Income (%	6)	8.0%	7.1%	1.13	7.2%	1.11	9.1%	0.88	5.0%	1.60
Return on Equity (%)		9.7%	3.1%	3.18	1.3%	7.45	4.6%	2.11	5.7%	1.70
Current Ratio		6.1	2.9	2.14	1.1	5.45	14.3	0.43	4.1	1.51
Days in Net Patient Accounts	s Receivable	38.0	85.9	0.44	210.1	0.18	49.3	0.77	37.4	1.01
Average Payment Period		26.4	125.5	0.21	460.7	0.06	35.0	0.75	37.4	0.71
Equity Financing (%)		84.6%	57.8%	1.46	38.6%	2.19	57.4%	1.47	81.1%	1.04
Long-Term Debt to Equity Ra	atio	0.0	0.4	0.11	0.9	0.05	0.1	0.35	0.1	0.61
Times Interest Earned		50.4	12.0	4.19	22.9	2.20	16.7	3.02	19.9	2.54
Total Asset Turnover		1.2	0.4	2.74	0.2	6.60	0.5	2.38	1.2	1.00
Average Age of Plant (Years	)	12.0	19.6	0.61	56.0	0.21	11.3	1.07	11.3	1.07
Increase (Decrease) Total No	et Patient Revenue	9.9%	3.9%	2.51	7.4%	1.33	3.0%	3.32	7.4%	1.33
Outpatient Gross Revenue (	% of Total GPR)	89.1%	67.6%	1.32	76.6%	1.16	82.2%	1.08	88.8%	1.00
Net Revenue Statistics										
Inpatient Net Revenue per D		\$14,518	\$19,469	0.75	\$17,024	0.85	\$12,086	1.20	\$13,849	1.05
Inpatient Net Revenue per D	ay	\$3,966	\$3,859	1.03	\$3,633	1.09	\$3,093	1.28	\$3,798	1.04
Outpatient Net Revenue per	Visit	\$693	\$875	0.79	\$979	0.71	\$740	0.94	\$616	1.13
Income State	ement	:	As	sets			Liabili	ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$185,791,590	Cash & Ca	sh Equivalents		\$27,362,250	Curre	nt Liabilities		\$6	5,249,597
Less Deductions	\$92,827,922	Net Patient	t Receivables		\$9,671,289	: Long-	Term Debt		\$2	2,996,048
Net Patient Revenue	\$92,963,668	Other Rece	eivables		\$81,925	Other	Liabilities		\$3	3,106,456
Plus Other Revenue	\$751,296					Sub	total		\$12	2,352,101
Total Revenue	\$93,714,965	Land, Build	lings & Equipmen	nt (Net)	\$15,875,959					
Less Expenses	\$89,463,255	Other Asse	ets		\$27,147,670	Unres	stricted Fund Ba	lance	\$67	7,786,992
Non-Operating Gains/Losses	\$3,540,216	:					icted Fund Balaı			\$0
Net Income	\$7,791,925	Total Asset	S		\$80,139,093	Total	Liabilities & Fun	d Balance	\$80	0,139,093

## 332 Froedtert Community Hospital - Oak Creek

7901 S 6th Street Oak Creek, WI 53154 Fiscal Year: Type:

07/01 to 06/30 GMS

General Medical & Surgical

County: Analysis Area: Milwaukee

Volume Group:

Milwaukee County (2B)

Control:

Other Not-For-Profit

				1		T			
		All GMS Ho	ospitals	Analysis	Area	Volume G	roup	FY 2023 vs.	
				2B		1			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	20.8%	61.5%	0.34	76.0%	0.27	13.7%	1.52	0.0%	N/A
Obstetrics	0.0%	41.1%	N/A	50.2%	N/A	0.0%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	92.5%	N/A	95.3%	N/A	0.0%	N/A
Total Hospital	20.8%	61.6%	0.34	76.0%	0.27	19.0%	1.09	0.0%	N/A
Average Census (Patients)									
Adult Medical-Surgical	0.8	24.9	0.03	84.6	0.01	1.7	0.49	0.0	N/A
Obstetrics	0.0	5.0	N/A	19.6	N/A	0.0	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	9.0	N/A	0.3	N/A	0.0	N/A
Total Hospital	0.8	44.9	0.02	130.7	0.01	2.5	0.34	0.0	N/A
Average Length of Stay (Days)									
Adult Medical-Surgical	2.4	4.5	0.53	5.4	0.45	3.5	0.70	0.0	N/A
Obstetrics	0.0	2.4	N/A	2.6	N/A	0.0	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	3.4	N/A	3.2	N/A	0.0	N/A
Total Hospital	2.4	4.9	0.50	6.0	0.40	4.4	0.55	0.0	N/A
Surgical Operations									
Inpatient	0	989	N/A	2,630	N/A	63	N/A	0	N/A
Outpatient	0	4,208	N/A	5,126	N/A	1,640	N/A	0	N/A
Inpatient as % of All Surgeries	0.0%	19.0%	N/A	33.9%	N/A	3.7%	N/A	0.0%	N/A
Outpatient Visits									
Non-Emergency Visits	56	131,799	0.00	218,170	0.00	15,186	0.00	0	N/A
Emergency Visits	8,390	16,822	0.50	34,394	0.24	3,910	2.15	0	N/A
Full-Time Equivalents (FTEs)				40.7	0.00	4.0			
Administrators	1.0	17.5	0.06	42.7	0.02	1.9	0.53	0.0	N/A
Nurses, Licensed	9.9	232.9	0.04	550.7	0.02	31.3	0.32	0.0	N/A
Ancillary Nursing Personnel	1.1	42.6	0.03	120.2	0.01	6.3	0.17	0.0	N/A
All Other Personnel	9.6	453.0	0.02	947.6	0.01	60.7	0.16	0.0	N/A
Total FTEs	21.5	746.0	0.03	1,661.2	0.01	100.2	0.21	0.0	N/A
FTEs per 100 Patient Census (Adjuste	ed)	40.0	0.50	,,,	0.45	40.0	0.54	0.0	N1/A
Administrators	6.5	12.3	0.53	14.4	0.45	12.8	0.51	0.0	N/A
Nurses, Licensed	64.3	163.8	0.39	185.1	0.35	213.7	0.30	0.0	N/A
Ancillary Nursing Personnel	7.0	30.0	0.23	40.4	0.17	43.1	0.16	0.0	N/A
All Other Personnel	62.3	318.6	0.20	318.5	0.20	414.9	0.15	0.0	N/A
Total FTEs	140.1	524.6	0.27	558.3	0.25	684.6	0.20	0.0	N/A
Total Hospital:	Contract with:			care-certified S		Newborn	•	0	
Beds Set Up & Staffed 4	Health Maintenance	Voc		verage Beds Us	ea	0	Bassi		0
Discharges 125	Organization (HM0	J) 103		)ischarges		0	Total I	3 irths	0

Yes

Discharges 125 Inpatient Days 303

Organization (HMO) Preferred Provider Organization (PPO)

Discharges Inpatient Days 0 Total Births 0 0 Newborn Days 0

# **332 Froedtert Community Hospital - Oak Creek** Oak Creek, WI 53154

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	4	125	303	20.8%	0.8	2.4
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	3	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	3	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	3	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	1	0	1.0	Surgical Personnel		0	0	0.0
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		0	0	0.0
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		0	0	0.0
Dental Hygienists	0	0	0.0	Occupational Therapists		0	0	0.0
Registered Nurses	8	7	9.9	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		0	0	0.0
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		0	0	0.0
Ancillary Nursing Personnel	0	2	1.1	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		3	3	4.8
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		2	4	3.8
Pharmacy Personnel	0	0	0.0					
Clinical Laboratory Personnel	1	0	1.0		Total	15	16	21.5

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 332 Froedtert Community Hospital - Oak Creek

Oak Creek, WI 53154			All GMS Hos	spitals	Analysis Are	a	Volume Gi	roup	FY 2023	3 vs.
Selected Financial Statistics		FY 2023	Value	Ratio	2B Value	Ratio	1 Value	Ratio	FY	Ratio
Gross Revenue as % of Total G	Fross Patient Revenue									
Medicare	\$10,937,076	38.6%	48.2%	0.80	47.5%	0.81	44.4%	0.87	0.0%	N/A
Medical Assistance	\$4,464,487	15.7%	14.2%	1.11	20.6%	0.76	14.1%	1.11	0.0%	N/A
Commercial	\$12,237,844	43.2%	32.4%	1.33	29.1%	1.48	37.2%	1.16	0.0%	N/A
All Other	\$710,546	2.5%	5.2%	0.48	2.7%	0.91	4.3%	0.59	0.0%	N/A
Deductions as % of Total Gross	s Patient Revenue									
Medicare	\$9,161,451	32.3%	37.1%	0.87	38.0%	0.85	25.2%	1.28	0.0%	N/A
Medical Assistance	\$4,052,097	14.3%	11.2%	1.28	16.0%	0.89	10.0%	1.43	0.0%	N/A
Commercial	\$6,255,818	22.1%	14.9%	1.48	14.2%	1.55	12.1%	1.83	0.0%	N/A
Charity Care	\$99,237	0.4%	0.7%	0.48	1.0%	0.37	0.3%	1.05	0.0%	N/A
Bad Debt	\$554,846	2.0%	0.8%	2.31	0.8%	2.57	0.8%	2.35	0.0%	N/A
All Other	\$343,947	1.2%	3.1%	0.39	1.4%	0.85	3.5%	0.35	0.0%	N/A
Total Deductions	\$20,467,396	72.2%	67.9%	1.06	71.4%	1.01	51.9%	1.39	0.0%	N/A
Other Revenue & Net Gains or										
Other Revenue as % of Total		0.0%	6.4%	N/A	9.2%	N/A	3.9%	N/A	0.0%	N/A
Net Gains/Losses as % of Ne	t Income	0.0%	11.1%	N/A	N/A	N/A	5.4%	N/A	0.0%	N/A
Expenses as % of Total Expens	ses									
Salary/Fringe Benefits	\$2,288,965	34.9%	41.6%	0.84	33.3%	1.05	47.1%	0.74	0.0%	N/A
Supplies & Services	\$3,010,854	46.0%	52.7%	0.87	61.4%	0.75	43.9%	1.05	0.0%	N/A
Capital Component	\$1,250,738	19.1%	5.7%	3.32	5.3%	3.63	9.0%	2.12	0.0%	N/A
Fiscal Statistics										
Operating Margin (%)		16.9%	6.4%	2.65	9.2%	1.84	7.7%	2.18	0.0%	N/A
Total Hospital Net Income (%	)	16.9%	7.1%	2.38	5.8%	2.92	8.1%	2.08	0.0%	N/A
Return on Equity (%)	,	18.1%	3.1%	5.92	4.0%	4.50	8.5%	2.12	0.0%	N/A
Current Ratio		6.8	2.9	2.37	13.4	0.51	2.4	2.82	0.0	N/A
Days in Net Patient Accounts	Receivable	64.7	85.9	0.75	55.9	1.16	60.0	1.08	0.0	N/A
Average Payment Period		13.0	125.5	0.10	25.4	0.51	45.4	0.29	0.0	N/A
Equity Financing (%)		97.1%	57.8%	1.68	88.1%	1.10	37.9%	2.56	0.0%	N/A
Long-Term Debt to Equity Rai	tio	0.0	0.4	N/A	0.1	N/A	1.0	N/A	0.0	N/A
Times Interest Earned		0.0	12.0	N/A	9.8	N/A	7.3	N/A	0.0	N/A
Total Asset Turnover		1.1	0.4	2.51	0.7	1.49	1.0	1.03	0.0	N/A
Average Age of Plant (Years)		1.4	19.6	0.07	13.4	0.10	5.6	0.24	0.0	N/A
Increase (Decrease) Total Ne		0.0%	3.9%	N/A	2.3%	N/A	7.6%	N/A	0.0%	N/A
Outpatient Gross Revenue (%		94.5%	67.6%	1.40	56.1%	1.68	83.4%	1.13	N/A	N/A
Net Revenue Statistics	·									
Inpatient Net Revenue per Dis	scharge	\$6,874	\$19,469	0.35	\$27,430	0.25	\$20,257	0.34	\$0	N/A
Inpatient Net Revenue per Da		\$2,781	\$3,859	0.72	\$4,579	0.61	\$3,306	0.84	\$0	N/A
Outpatient Net Revenue per \		\$897	\$875	1.03	\$907	0.99	\$992	0.90	<b>\$</b> 0	N/A
		;		1	φοσι	;			d Balances	14//
Income States	\$28,349,953	Cach & Ca		sets	\$0	Curro	nt Liabilities	lies & Full		¢214 607
Gross Patient Revenue (GPR) Less Deductions	\$20,467,396	Cash & Cash Equivalents  Net Patient Receivables		\$1,396,600		Term Debt			\$214,607	
Net Patient Revenue						, .				\$0 \$0
	\$7,882,557	Other Receivables		\$0		Liabilities			\$0	
Plus Other Revenue	\$0 \$7,992,557	Land, Buildings & Equipment (Net)		<b>¢</b> E 000 404	Sub	ototal			\$214,607	
Total Revenue	\$7,882,557			it (Net)	\$5,892,484	Llores	stricted Fund De	lanca	φ-	7 407 400
Less Expenses	\$6,550,557	Other Assets		\$63,009	09 Unrestricted Fund Balance Restricted Fund Balance		\$1	7,137,486		
Non-Operating Gains/Losses	\$0 \$4,333,000	Tatal Asset	_		Φ7 050 000				φ-	\$0 7 252 003
Net Income	\$1,332,000	Total Asset	S		\$7,352,093	iotal	Liabilities & Fun	ia Balance	\$1	7,352,093

## 098 ProHealth Oconomowoc Memorial Hospital

791 Summit Avenue Oconomowoc, WI 53066

262-569-9400

Fiscal Year: Type:

Control:

10/01 to 09/30

GMS

General Medical & Surgical Other Not-For-Profit

County: Analysis Area: Waukesha Southeastern (2A)

Volume Group:

		All GMS H	lospitals	Analysis 2A	Area	Volume G 5	roup	FY 2023	vs. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									_
Adult Medical-Surgical	63.0%	61.5%	1.02	63.8%	0.99	54.8%	1.15	72.9%	0.86
Obstetrics	23.0%	41.1%	0.56	44.7%	0.06	34.5%	0.67	23.0%	1.00
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	49.1%	61.6%	0.80	63.4%	0.77	59.6%	0.82	55.9%	0.88
Average Census (Patients)									
Adult Medical-Surgical	22.0	24.9	0.88	22.9	0.96	15.8	1.39	25.5	0.86
Obstetrics	2.8		0.55	5.1	0.54	2.9	0.94	2.8	1.00
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	30.9	44.9	0.69	42.7	0.72	29.6	1.04	35.2	0.88
Average Length of Stay (Days)									
Adult Medical-Surgical	4.2	4.5	0.93	4.3	0.98	4.2	1.02	4.8	0.89
Obstetrics	2.2		0.91	2.3	0.95	2.3	0.95	2.4	0.93
Pediatrics	0.0	3.8	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	4.0	4.9	0.83	4.5	0.90	4.4	0.92	4.6	0.88
Surgical Operations									
Inpatient	570	989	0.58	1,038	0.55	409	1.39	501	1.14
Outpatient	2,491	4,208	0.59	4,019	0.62	2,735	0.91	2,643	0.94
Inpatient as % of All Surgeries	18.6%	19.0%	0.98	20.5%	0.91	13.0%	1.43	15.9%	1.17
Outpatient Visits									
Non-Emergency Visits	71,336	131,799	0.54	117,094	0.61	92,528	0.77	69,318	1.03
Emergency Visits	14,218	16,822	0.85	18,746	0.76	17,976	0.79	13,524	1.05
Full-Time Equivalents (FTEs)									
Administrators	0.0	17.5	N/A	14.2	N/A	12.7	N/A	0.0	N/A
Nurses, Licensed	94.0	232.9	0.40	188.0	0.50	137.2	0.68	101.9	0.92
Ancillary Nursing Personnel	20.3	42.6	0.48	37.4	0.54	29.9	0.68	17.8	1.14
All Other Personnel	146.6	453.0	0.32	333.2	0.44	239.1	0.61	138.7	1.06
Total FTEs	260.9	746.0	0.35	572.8	0.46	418.9	0.62	258.4	1.01
FTEs per 100 Patient Census (Ad	djusted)								
Administrators	0.0	12.3	N/A	10.1	N/A	10.9	N/A	0.0	N/A
Nurses, Licensed	72.3	163.8	0.44	134.3	0.54	117.7	0.61	81.2	0.89
Ancillary Nursing Personnel	15.6	30.0	0.52	26.7	0.59	25.6	0.61	14.2	1.10
All Other Personnel	112.8	318.6	0.35	238.0	0.47	205.0	0.55	110.5	1.02
Total FTEs	200.7	524.6	0.38	409.2	0.49	359.2	0.56	205.9	0.97
Total Hospital:	Contract with:					Newborn Nursery:			
Beds Set Up & Staffed	63 Health Maintenan	Vaa			Average Beds Used		Bassinets		5
Discharges 2	2,807 Organization (H	MO)	D	ischarges		0	Total	Births	433

Discharges 2,807 Inpatient Days 11,289

Organization (HMO) Preferred Provider Organization (PPO)

Yes Yes Discharges Inpatient Days

Total Births 0 0 Newborn Days

747

# 098 ProHealth Oconomowoc Memorial Hospital

Oconomowoc, WI 53066

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	09/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	2	35	1,895	8,048	63.0%	22.0	4.2
Orthopedic	3	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	4	0	0	0	0.0%	0.0	0.0
Hospice	3	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	2	12	458	1,008	23.0%	2.8	2.2
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	3	11	412	1,365	34.0%	3.7	3.3
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	5	433	868	47.6%	2.4	2.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		N	lumber	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	F	ull-Time	Part-Time	FTE
Administrators/Assistant Administrators	0	0	0.0	Surgical Personnel		7	3	8.1
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		14	9	16.3
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		3	2	4.2
Dental Hygienists	0	0	0.0	Occupational Therapists		4	7	6.7
Registered Nurses	66	60	94.0	Occupational Therapy Assistants/Aides		0	1	0.5
Certified Nurse Midwives	0	0	0.0	Physical Therapists		12	6	14.6
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		1	3	2.0
Ancillary Nursing Personnel	13	32	20.3	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		15	10	20.5
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		46	20	54.1
Pharmacy Personnel	15	7	18.0					
Clinical Laboratory Personnel	0	0	0.0		Total	197	163	260.9

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 098 ProHealth Oconomowoc Memorial Hospital

Oconomowoc, WI 53066	omonai moopitai		All GMS Hos	spitals	Analysis Are	а	Volume Gr	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	2A Value	Ratio	5 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$281,867,602	58.7%	48.2%	1.22	53.0%	1.11	51.3%	1.14	58.5%	1.00
Medical Assistance	\$30,957,045	6.4%	14.2%	0.45	11.4%	0.57	15.3%	0.42	6.2%	1.03
Commercial	\$163,744,778	34.1%	32.4%	1.05	32.8%	1.04	29.5%	1.15	34.5%	0.99
All Other	\$3,987,113	0.8%	5.2%	0.16	2.8%	0.30	3.8%	0.22	0.8%	1.04
Deductions as % of Total Gros	ss Patient Revenue									
Medicare	\$237,716,703	49.5%	37.1%	1.33	43.5%	1.14	39.7%	1.25	48.6%	1.02
Medical Assistance	\$27,329,792	5.7%	11.2%	0.51	9.4%	0.61	12.1%	0.47	5.5%	1.04
Commercial	\$84,437,525	17.6%	14.9%	1.18	15.9%	1.11	13.1%	1.34	17.5%	1.01
Charity Care	\$2,829,265	0.6%	0.7%	0.81	0.8%	0.72	0.8%	0.72	0.6%	0.97
Bad Debt	\$3,240,311	0.7%	0.8%	0.80	0.9%	0.75	1.2%	0.57	0.6%	1.07
All Other	\$0	0.0%	3.1%	N/A	1.8%	N/A	2.2%	N/A	0.0%	N/A
Total Deductions	\$355,553,596	74.0%	67.9%	1.09	72.2%	1.02	69.2%	1.07	72.7%	1.02
Other Revenue & Net Gains or					: =:=:=::::::::::::::::		<del></del>			:::×
Other Revenue as % of Tota		2.6%	6.4%	0.41	4.3%	0.61	3.8%	0.68	2.9%	0.90
Net Gains/Losses as % of Net		1.0%	11.1%	0.09	N/A	N/A	15.2%	0.06	0.5%	1.90
Expenses as % of Total Expen						: ?/:				
Salary/Fringe Benefits	\$40,720,766	32.3%	41.6%	0.78	38.8%	0.83	40.1%	0.81	28.4%	1.14
Supplies & Services	\$72,479,040	57.6%	52.7%	1.09	53.3%	1.08	54.4%	1.06	61.0%	0.94
Capital Component	\$12,690,736	10.1%	5.7%	1.75	7.9%	1.27	5.5%	1.84	10.6%	0.95
Fiscal Statistics	Ψ12,090,7301	10.1.70		!:/.Ÿ	1.370	!		!:97	10.0 /0	
Operating Margin (%)		1.9%	6.4%	0.30	9.2%	0.21	5.0%	0.38	4.8%	0.39
Total Hospital Net Income (%	6)	1.9%	7.1%	0.27	8.1%	0.24	5.8%	0.33	4.9%	0.40
Return on Equity (%)	0)	2.2%	3.1%	0.27	4.9%	0.24	2.3%	0.93	5.1%	0.40
Current Ratio		2.2 /0	2.9	0.70	12.4	0.44	2.8	0.93	3.4	0.42
Days in Net Patient Accounts	s Possivable	49.3	85.9	0.57	50.4	0.19	86.5	0.63	44.9	1.10
	S Necelvable	32.6	125.5	0.37	31.3	1.04	128.9	0.37	29.1	1.10
Average Payment Period		3.6%	57.8%	0.26	85.9%	0.04	62.5%	0.25	34.7%	0.10
Equity Financing (%) Long-Term Debt to Equity Ra	atio				0.1	0.0 <del>4</del> N/A				
Times Interest Earned	allo	0.0 1.8	0.4	N/A	8.8	0.20	0.3	N/A	0.0	N/A
Total Asset Turnover		1.0	12.0 0.4	0.15 2.61			12.9 0.4	0.14 2.83	3.0	0.60
	`	15.1			0.6	1.83			1.1	1.06
Average Age of Plant (Years			19.6	0.77	11.9	1.27	21.5	0.70	14.2	1.06
Increase (Decrease) Total No		1.1%	3.9%	0.27	0.8%	1.26	0.2%	5.53	1.1%	0.95
Outpatient Gross Revenue (	% of lotal GPR)	74.4%	67.6%	1.10	68.7%	1.08	74.2%	1.00	73.5%	1.01
Net Revenue Statistics		<b>#</b> 40.000	<b>#40.400</b>	0.00	<b>#44.000</b>	0.04	<b>#40.504</b>	0.00	<b>#</b> 40.000	0.04
Inpatient Net Revenue per D		\$12,333	\$19,469	0.63	\$14,690	0.84	\$12,524	0.98	\$13,609	0.91
Inpatient Net Revenue per D		\$2,848	\$3,859	0.74	\$3,206	0.89	\$2,770	1.03	\$3,143	0.91
Outpatient Net Revenue per	Visit	\$1,094	\$875	1.25	\$746	1.47	\$766	1.43	\$1,083	1.01
Income State			As	sets		1	Liabili	ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$480,556,538	Cash & Ca	sh Equivalents		\$2,293,036	Curre	nt Liabilities		\$10	),468,705
Less Deductions	\$355,553,596	Net Patient	t Receivables		\$16,886,736	: Long-	Term Debt			\$0
Net Patient Revenue	\$125,002,942	Other Rece	eivables		\$110,121	Other	Liabilities		\$100	),336,604
Plus Other Revenue	\$3,340,886					Sub	total		\$110	0,805,309
Total Revenue	\$128,343,828	Land, Build	lings & Equipmen	nt (Net)	\$89,599,839	:				
Less Expenses	\$125,890,542	Other Asse	ets		\$6,072,702	Unres	stricted Fund Ba	lance	\$4	1,157,125
Non-Operating Gains/Losses	\$23,899					Restr	icted Fund Balaı	nce		\$324,965
Net Income	\$2,477,185	Total Asset	S		\$114,962,434	Total	Liabilities & Fun	d Balance	\$114	1,962,434

## 306 Bellin Health Oconto Hospital

820 Arbutus Avenue Oconto, WI 54153 920-835-1100

Inpatient Days

229

Preferred Provider

Organization (PPO)

Fiscal Year: Type:

10/01 to 09/30 GMS

Inpatient Days

1,478

Newborn Days

0

Critical Access Hospital

County: Analysis Area: Oconto

alysis Area: Northeastern (4)

Volume Group:

Oddito, vvi o+ 100		U	11110017100033 111	Jopital	volunic C	noup. +			
920-835-1100		Contr	ol: O	ther Not-For-Pro	ofit				
		All GMS Ho	ospitals	Analysis	Area	Volume G	Group	FY 2023 vs	s. 2022
			•	4		4			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									<u>.</u>
Adult Medical-Surgical	6.3%	61.5%	0.10	54.9%	0.11	42.9%	0.15	5.6%	1.12
Obstetrics	0.0%	41.1%	N/A	36.7%	N/A	20.5%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	19.4%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	6.3%	61.6%	0.10	53.2%	0.12	39.2%	0.16	5.6%	1.12
Average Census (Patients)									
Adult Medical-Surgical	0.6	24.9	0.03	24.8	0.03	9.2	0.07	0.6	1.12
Obstetrics	0.0	5.0	N/A	4.3	N/A	1.1	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	0.4	N/A	0.0	N/A	0.0	N/A
Total Hospital	0.6	44.9	0.01	44.4	0.01	12.6	0.05	0.6	1.12
Average Length of Stay (Days)									
Adult Medical-Surgical	2.9	4.5	0.65	4.0	0.73	3.7	0.78	3.6	0.82
Obstetrics	0.0	2.4	N/A	2.4	N/A	2.0	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	2.9	N/A	2.0	N/A	0.0	N/A
Total Hospital	2.9	4.9	0.60	4.3	0.69	3.8	0.78	3.6	0.82
Surgical Operations									
Inpatient	6	989	0.01	829	0.01	224	0.03	4	1.50
Outpatient	1,325	4,208	0.31	6,019	0.22	2,033	0.65	1,218	1.09
Inpatient as % of All Surgeries	0.5%	19.0%	0.02	12.1%	0.04	9.9%	0.05	0.3%	1.38
Outpatient Visits									
Non-Emergency Visits	21,265	131,799	0.16	197,548	0.11	77,115	0.28	18,889	1.13
Emergency Visits	3,386	16,822	0.20	18,660	0.18	11,550	0.29	2,912	1.16
Full-Time Equivalents (FTEs)									
Administrators	5.0	17.5	0.29	19.4	0.26	10.6	0.47	5.0	1.00
Nurses, Licensed	128.1	232.9	0.55	276.2	0.46	97.4	1.32	129.2	0.99
Ancillary Nursing Personnel	5.3	42.6	0.12	44.0	0.12	15.0	0.35	5.4	0.98
All Other Personnel	179.7	453.0	0.40	479.5	0.37	210.0	0.86	185.9	0.97
Total FTEs	318.1	746.0	0.43	819.1	0.39	333.0	0.96	325.6	0.98
FTEs per 100 Patient Census (Adjusted	(k								
Administrators	11.2	12.3	0.91	10.2	1.10	15.0	0.74	13.7	0.81
Nurses, Licensed	285.7	163.8	1.74	144.4	1.98	138.1	2.07	354.9	0.81
Ancillary Nursing Personnel	11.8	30.0	0.39	23.0	0.51	21.2	0.56	14.9	0.79
All Other Personnel	400.8	318.6	1.26	250.7	1.60	297.9	1.35	510.9	0.78
Total FTEs	709.5	524.6	1.35	428.2	1.66	472.2	1.50	894.4	0.79
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:	_	Newborn	Nursery:	
Beds Set Up & Staffed 10	Health Maintenance			verage Beds Us		7	Bassir		0
Discharges 78	Organization (HMC	)) Yes		ischarges		73	Total E	Births	0
loon attack Davis	•	•	1	4: D		4 470	N.L In	D	^

Yes

## 306 Bellin Health Oconto Hospital

Oconto, WI 54153

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	09/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	2	10	78	229	6.3%	0.6	2.9
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	5	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	3	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	3	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	4	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		N	umber	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Fι	ıll-Time	Part-Time	FTE
Administrators/Assistant Administrators	5	0	5.0	Surgical Personnel		7	3	7.8
Physicians & Dentists	15	20	20.5	Radiological Services Personnel		14	4	14.7
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		0	0	0.0
Dental Hygienists	0	0	0.0	Occupational Therapists		0	4	0.3
Registered Nurses	53	38	67.1	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	1	0.3	Physical Therapists		1	10	1.8
Licensed Practical Nurses	26	24	34.0	Physical Therapy Assistants/Aides		1	0	1.0
Ancillary Nursing Personnel	3	7	5.3	Recreational Therapists		0	0	0.0
Physician Assistants	8	11	10.5	Dietitians & Nutritionists		0	3	0.8
Nurse Practitioners	23	13	26.9	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		2	0	2.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		19	23	27.3
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		44	16	51.9
Pharmacy Personnel	4	3	4.7					
Clinical Laboratory Personnel	9	7	12.0	-	Total	252	204	318.1

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 306 Bellin Health Oconto Hospital

306 Bellin Health Oconto Hospi	ital		_	i	•		1		_	
Oconto, WI 54153			All GMS Ho	spitals	Analysis Are	a	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	4 Value	Ratio	4 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$92,043,315	46.1%	48.2%	0.96	48.2%	0.96	47.9%	0.96	46.3%	1.00
Medical Assistance	\$25,905,860	13.0%	14.2%	0.91	12.5%	1.04	13.8%	0.94	11.7%	1.11
Commercial	\$72,103,293	36.1%	32.4%	1.11	33.9%	1.07	33.5%	1.08	37.2%	0.97
All Other	\$9,736,906	4.9%	5.2%	0.93	5.4%	0.89	4.8%	1.02	4.9%	1.00
Deductions as % of Total Gro										
Medicare	\$59,987,582	30.0%	37.1%	0.81	37.4%	0.80	33.7%	0.89	30.2%	0.99
Medical Assistance	\$18,249,624	9.1%	11.2%	0.82	10.1%	0.90	10.5%	0.87	7.6%	1.20
Commercial	\$25,658,099	12.8%	14.9%	0.86	15.8%	0.81	14.1%	0.91	13.1%	0.98
Charity Care	\$1,306,036	0.7%	0.7%	0.90	0.5%	1.23	0.6%	1.07	1.2%	0.56
Bad Debt	\$2,255,748	1.1%	0.8%	1.33	0.8%	1.45	1.0%	1.09	1.1%	1.05
All Other	\$6,039,126	3.0%	3.1%	0.97	3.5%	0.86	2.9%	1.03	2.8%	1.08
Total Deductions	\$113,496,215	56.8%	67.9%	0.84	68.2%	0.83	62.8%	0.90	56.0%	1.01
Other Revenue & Net Gains o		99.9./								! ! ! !
Other Revenue as % of Total		5.3%	6.4%	0.83	3.6%	1.47	6.2%	0.85	4.1%	1.29
Net Gains/Losses as % of N		N/A	11.1%	N/A	14.6%	N/A	28.7%	N/A	0.0%	N/A
Expenses as % of Total Expenses						: : : : :	<del></del>			
Salary/Fringe Benefits	\$40,206,009	49.0%	41.6%	1.18	43.1%	1.14	47.2%	1.04	48.2%	1.02
Supplies & Services	\$33,536,375	40.9%	52.7%	0.78	50.8%	0.81	46.1%	0.89	40.1%	1.02
Capital Component	\$8,318,051	10.1%	5.7%	1.76	6.2%	1.64	6.7%	1.52	11.7%	0.87
Fiscal Statistics	ψο,ο το,οσ τι	10.1.70		! . / . 9				!:94		0.07
Operating Margin (%)		10.0%	6.4%	1.57	10.1%	0.99	6.7%	1.50	5.0%	1.98
Total Hospital Net Income (9	%)	10.0%	7.1%	1.40	11.6%	0.86	9.1%	1.10	5.0%	1.98
Return on Equity (%)	,o)	17.6%	3.1%	5.77	7.9%	2.23	4.6%	3.83	7.3%	2.41
Current Ratio		3.8	2.9	1.33	6.2	0.62	14.3	0.27	2.5	1.55
Days in Net Patient Account	s Peceivable	39.2	85.9	0.46	54.4	0.72	49.3	0.80	40.9	0.96
Average Payment Period	S Neceivable	23.7	125.5	0.40	44.2	0.72	35.0	0.68	42.9	0.55
Equity Financing (%)		46.3%	57.8%	0.19	79.9%	0.58	57.4%	0.81	25.3%	1.83
Long-Term Debt to Equity R	otio	0.7	0.4	1.69	0.1	4.52	0.1	5.18	1.7	0.39
Times Interest Earned	allo	8.7	12.0	0.73	18.0	0.49	16.7	0.52	3.5	2.50
Total Asset Turnover		1.8	0.4	4.14	0.7	2.65	0.5	3.59	3.5 1.4	1.22
	. \	8.0	19.6	0.41	11.5	0.70	11.3	0.71	6.5	1.24
Average Age of Plant (Years										
Increase (Decrease) Total N		7.3%	3.9%	1.85	3.8%	1.94	3.0%	2.46	-2.7%	N/A
Outpatient Gross Revenue ( Net Revenue Statistics	% of Iolai GPR)	98.1%	67.6%	1.45	75.5%	1.30	82.2%	1.19	98.3%	1.00
	Nigoborgo	¢40 E20	¢10.460	0.54	¢44.744	0.70	¢42.006	0.07	\$19.731	0.52
Inpatient Net Revenue per D		\$10,538	\$19,469	0.54	\$14,714	0.72	\$12,086	0.87	+ -, -	0.53
Inpatient Net Revenue per D		\$874	\$3,859	0.23	\$3,218	0.27	\$3,093	0.28	\$1,676	0.52
Outpatient Net Revenue per		\$3,523	\$875	4.03	\$732	4.82	\$740	4.76	\$3,643	0.97
Income State				ssets				ities & Fun	d Balances	
Gross Patient Revenue (GPR)	\$199,789,375		sh Equivalents		\$5,377,018		nt Liabilities			5,049,937
Less Deductions	\$113,496,215		t Receivables		\$9,278,660	, •	Term Debt			5,837,833
Net Patient Revenue	\$86,293,160	Other Rece	eivables		\$3,071,801		Liabilities			6,757,365
Plus Other Revenue	\$4,857,804			. (1)	<b>***</b>	Sub	total		\$27	7,645,135
Total Revenue	\$91,150,962		dings & Equipmer	nt (Net)	\$20,978,904					
Less Expenses	\$82,060,435	Other Asse	ets		\$12,813,750		stricted Fund Ba			3,874,998
Non-Operating Gains/Losses	-\$82	<u> </u>					icted Fund Bala			\$947,929
Net Income	\$9,090,445	Total Asset	is		\$51,520,133	Total	Liabilities & Fur	nd Balance	\$51	1,520,133

## 101 St Clare Memorial Hospital

855 South Main Street Oconto Falls, WI 54154

920-846-3444

Fiscal Year: Type:

Control:

07/01 to 06/30

Religious Organization

GMS Critical Access Hospital

Ana Volu Oconto

Analysis Area: Northeastern (4)

Volume Group:

County:

		All GMS Ho	ospitals	Analysis	Area	Volume G 2	roup	FY 2023 vs	. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Z Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)	1 1 2020	Value	ratio	Value	ratio	Value	ratio	1 1 2022	rtatio
Adult Medical-Surgical	9.8%	61.5%	0.16	54.9%	0.18	19.5%	0.50	11.2%	0.87
Obstetrics	0.0%	41.1%	0.10 N/A	36.7%	0.16 N/A	12.6%	0.30 N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	19.4%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	9.8%	61.6%	0.16	53.2%	0.18	19.6%	0.50	11.2%	0.87
Average Census (Patients)			0. 10			10.070	0.00	! ! <del>. / </del> / !	
Adult Medical-Surgical	2.2	24.9	0.09	24.8	0.09	2.6	0.83	2.2	0.96
Obstetrics	0.0	5.0	N/A	4.3	N/A	0.5	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	0.4	N/A	0.0	N/A	0.0	N/A
Total Hospital	2.2	44.9	0.05	44.4	0.05	2.9	0.74	2.2	0.96
Average Length of Stay (Days)									
Adult Medical-Surgical	4.3	4.5	0.94	4.0	1.05	3.6	1.17	4.2	1.02
Obstetrics	0.0	2.4	N/A	2.4	N/A	1.8	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	2.9	N/A	0.0	N/A	0.0	N/A
Total Hospital	4.3	4.9	0.88	4.3	1.00	3.2	1.32	4.1	1.03
Surgical Operations	:::		9.99				::: <del>*</del>		
Inpatient	22	989	0.02	829	0.03	169	0.13	42	0.52
Outpatient	648	4,208	0.15	6,019	0.11	1,744	0.37	787	0.82
Inpatient as % of All Surgeries	3.3%	19.0%	0.17	12.1%	0.27	8.9%	0.37	5.1%	0.65
Outpatient Visits									
Non-Emergency Visits	13,714	131,799	0.10	197,548	0.07	28,500	0.48	14,092	0.97
Emergency Visits	5,524	16,822	0.33	18,660	0.30	5,439	1.02	5,188	1.06
Full-Time Equivalents (FTEs)									
Administrators	7.6	17.5	0.44	19.4	0.39	5.9	1.30	7.3	1.05
Nurses, Licensed	37.2	232.9	0.16	276.2	0.13	39.4	0.95	37.2	1.00
Ancillary Nursing Personnel	7.1	42.6	0.17	44.0	0.16	6.0	1.19	6.3	1.13
All Other Personnel	56.1	453.0	0.12	479.5	0.12	78.1	0.72	57.2	0.98
Total FTEs	108.1	746.0	0.14	819.1	0.13	129.4	0.84	108.1	1.00
FTEs per 100 Patient Census (Adjusted)									
Administrators	49.9	12.3	4.06	10.2	4.91	29.9	1.67	40.4	1.24
Nurses, Licensed	242.7	163.8	1.48	144.4	1.68	199.9	1.21	205.3	1.18
Ancillary Nursing Personnel	46.5	30.0	1.55	23.0	2.02	30.4	1.53	35.0	1.33
All Other Personnel	365.7	318.6	1.15	250.7	1.46	396.6	0.92	315.9	1.16
Total FTEs	704.8	524.6	1.34	428.2	1.65	656.8	1.07	596.6	1.18
Total Hospital:	Contract with:	•	Medi	care-certified S	wing Beds:		Newborn	Nurserv:	

lotal Hospital:	
Beds Set Up & Staffed	22
Discharges	184
Inpatient Days	785

Contract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

Yes Yes Medicare-certified Swing Beds: Average Beds Used Discharges Inpatient Days

0 159 2,710 Newborn Nursery:
Bassinets
Total Births
Newborn Days

0

0

0

# 101 St Clare Memorial Hospital

Oconto Falls, WI 54154

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	22	184	785	9.8%	2.2	4.3
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	4	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	5	0	0	0	0.0%	0.0	0.0
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	5	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	7	4	7.6	Surgical Personnel	0	1	0.7
Physicians & Dentists	0	0	0.0	Radiological Services Personnel	2	3	5.0
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	1	3	4.4
Dental Hygienists	0	0	0.0	Occupational Therapists	1	1	1.2
Registered Nurses	11	31	29.4	Occupational Therapy Assistants/Aides	0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists	2	1	2.6
Licensed Practical Nurses	0	1	0.6	Physical Therapy Assistants/Aides	0	1	0.1
Ancillary Nursing Personnel	3	8	7.1	Recreational Therapists	0	0	0.0
Physician Assistants	0	2	1.5	Dietitians & Nutritionists	0	1	0.2
Nurse Practitioners	2	4	4.1	Psychologists	0	0	0.0
Certified Registered Nurse Anesthetists	3	1	3.1	Social Workers	0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals	1	7	4.2
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel	8	17	16.2
Pharmacy Personnel	6	7	9.2				
Clinical Laboratory Personnel	5	6	9.3	Τ	Total 52	102	108.1

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

# 101 St Clare Memorial Hospital

Oconto Falls, WI 54154	•		All GMS Hos	spitals	Analysis Are	ea	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	4 Value	Ratio	2 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$38,302,769	51.5%	48.2%	1.07	48.2%	1.07	47.8%	1.08	47.9%	1.07
Medical Assistance	\$17,526,758	23.6%	14.2%	1.66	12.5%	1.89	12.9%	1.83	26.5%	0.89
Commercial	\$15,663,443	21.1%	32.4%	0.65	33.9%	0.62	35.2%	0.60	22.0%	0.96
All Other	\$2,906,895	3.9%	5.2%	0.75	5.4%	0.72	4.2%	0.93	3.6%	1.09
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$24,342,762	32.7%	37.1%	0.88	37.4%	0.87	28.9%	1.13	26.7%	1.23
Medical Assistance	\$12,176,510	16.4%	11.2%	1.46	10.1%	1.61	8.0%	2.04	16.7%	0.98
Commercial	\$8,000,994	10.8%	14.9%	0.72	15.8%	0.68	13.7%	0.78	10.5%	1.03
Charity Care	\$376,982	0.5%	0.7%	0.69	0.5%	0.95	0.6%	0.90	0.9%	0.53
Bad Debt	\$800,095	1.1%	0.8%	1.27	0.8%	1.38	0.8%	1.31	1.6%	0.69
All Other	\$2,080,281	2.8%	3.1%	0.89	3.5%	0.79	5.2%	0.54	2.5%	1.14
Total Deductions	\$47,777,624	64.2%	67.9%	0.95	68.2%	0.94	57.3%	1.12	58.8%	1.09
Other Revenue & Net Gains										
Other Revenue as % of Tot		21.9%	6.4%	3.42	3.6%	6.02	2.9%	7.42	17.7%	1.24
Net Gains/Losses as % of N	Net Income	60.4%	11.1%	5.46	14.6%	4.14	7.9%	7.66	N/A	N/A
Expenses as % of Total Expe	nses									
Salary/Fringe Benefits	\$10,863,209	32.3%	41.6%	0.78	43.1%	0.75	41.9%	0.77	31.6%	1.02
Supplies & Services	\$21,139,970	62.9%	52.7%	1.19	50.8%	1.24	51.7%	1.22	63.3%	0.99
Capital Component	\$1,602,847	4.8%	5.7%	0.83	6.2%	0.77	6.4%	0.74	5.1%	0.93
Fiscal Statistics										
Operating Margin (%)		1.4%	6.4%	0.22	10.1%	0.14	12.9%	0.11	11.3%	0.12
Total Hospital Net Income (	%)	3.4%	7.1%	0.48	11.6%	0.29	13.9%	0.25	7.0%	0.49
Return on Equity (%)		3.5%	3.1%	1.15	7.9%	0.44	1.2%	3.00	6.3%	0.56
Current Ratio		0.3	2.9	0.10	6.2	0.04	1.0	0.28	0.3	0.99
Days in Net Patient Accoun	ts Receivable	63.9	85.9	0.74	54.4	1.17	442.3	0.14	67.5	0.95
Average Payment Period		281.0	125.5	2.24	44.2	6.36	1183.6	0.24	326.9	0.86
Equity Financing (%)		26.5%	57.8%	0.46	79.9%	0.33	33.2%	0.80	14.6%	1.81
Long-Term Debt to Equity F	Ratio	0.0	0.4	N/A	0.1	N/A	1.2	N/A	0.9	N/A
Times Interest Earned		14.6	12.0	1.21	18.0	0.81	46.5	0.31	28.3	0.52
Total Asset Turnover		1.0	0.4	2.35	0.7	1.50	0.1	12.00	0.9	1.06
Average Age of Plant (Year	s)	14.5	19.6	0.74	11.5	1.27	99.6	0.15	12.3	1.18
Increase (Decrease) Total N	Net Patient Revenue	-13.3%	3.9%	N/A	3.8%	N/A	20.1%	N/A	5.0%	N/A
Outpatient Gross Revenue	(% of Total GPR)	86.9%	67.6%	1.29	75.5%	1.15	85.5%	1.02	87.6%	0.99
Net Revenue Statistics										
Inpatient Net Revenue per		\$15,525	\$19,469	0.80	\$14,714	1.06	\$16,973	0.91	\$19,238	0.81
Inpatient Net Revenue per	Day	\$1,544	\$3,859	0.40	\$3,218	0.48	\$3,576	0.43	\$1,850	0.83
Outpatient Net Revenue pe	r Visit	\$1,131	\$875	1.29	\$732	1.55	\$948	1.19	\$1,287	0.88
Income State	tement	:	As	sets	•			ities & Fun	d Balances	
Gross Patient Revenue (GPR)	\$74,399,865	Cash & Ca	sh Equivalents		-\$63,042	Curre	nt Liabilities		\$24	4,894,613
Less Deductions	\$47,777,624	Net Patien	t Receivables		\$4,658,219	: Long-	Term Debt			\$0
Net Patient Revenue	\$26,622,241	Other Rece	eivables		\$306,431	Other	Liabilities			\$79,171
Plus Other Revenue	\$7,456,241	:				Sub	total		\$24	1,973,784
Total Revenue	\$34,078,482	Land, Build	lings & Equipmer	nt (Net)	\$9,626,424					
Less Expenses	\$33,606,026	Other Asse	ets		\$19,447,999		tricted Fund Ba		\$9	9,002,247
Non-Operating Gains/Losses	\$720,546	:					cted Fund Bala			\$0
Net Income	\$1,193,003	Total Asset	S		\$33,976,031	Total I	Liabilities & Fun	id Balance	\$33	3,976,031

102 Osceola Medical Center

2600 65th Avenue, PO Box 218

Organization (PPO)

No

Osceola, WI 54020 715-294-2111

Fiscal Year: 01/01 to 12/31

Type: GMS

Control:

Critical Access Hospital Other Not-For-Profit

County: Polk

West Central (5A) Analysis Area:

Volume Group:

			All GMS Ho	spitals	Analysis <i>i</i> 5A	Area	Volume Group 2		FY 2023	vs. 2022
Selected Utilization Statistics		FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)										
Adult Medical-Surgical		32.3%	61.5%	0.53	56.8%	0.57	19.5%	1.66	26.2%	1.23
Obstetrics		12.6%	41.1%	0.31	34.7%	0.01	12.6%	1.00	8.6%	1.46
Pediatrics		0.0%	67.0%	N/A	0.0%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital		24.5%	61.6%	0.40	54.3%	0.45	19.6%	1.25	19.4%	1.26
Average Census (Patients)										
Adult Medical-Surgical		2.6	24.9	0.10	12.6	0.21	2.6	1.00	2.1	1.23
Obstetrics		0.5	5.0	0.10	2.6	0.19	0.5	1.00	0.3	1.46
Pediatrics		0.0	1.7	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital		3.2	44.9	0.07	18.5	0.17	2.9	1.10	2.5	1.26
Average Length of Stay (Days)										
Adult Medical-Surgical		3.0	4.5	0.67	4.3	0.70	3.6	0.84	3.3	0.91
Obstetrics		1.8	2.4	0.76	2.3	0.81	1.8	1.00	1.6	1.14
Pediatrics		0.0	3.8	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital		4.6	4.9	0.94	4.4	1.04	3.2	1.41	2.6	1.74
Surgical Operations										
Inpatient		27	989	0.03	358	0.08	169	0.16	48	0.56
Outpatient		1,780	4,208	0.42	2,715	0.66	1,744	1.02	1,900	0.94
Inpatient as % of All Surgeries		1.5%	19.0%	0.08	11.6%	0.13	8.9%	0.17	2.5%	0.61
Outpatient Visits					00.405	0.00	00.500			
Non-Emergency Visits		30,630	131,799	0.23	80,185	0.38 0.46	28,500	1.07	34,584	0.89
Emergency Visits		4,037	16,822	0.24	8,854		5,439	0.74	3,993	1.01
Full-Time Equivalents (FTEs)					40.4	3.62	<b>5</b> 0	0.40		
Administrators		37.6	17.5	2.15	10.4	0.39	5.9 39.4	6.40	4.0	9.41
Nurses, Licensed		51.2	232.9	0.22	132.4	1.16	59.4 6.0	1.30	37.4	1.37
Ancillary Nursing Personnel		24.2	42.6	0.57	20.9	0.36	78.1	4.04	5.0	4.87
All Other Personnel		99.9	453.0	0.22	273.9 437.6	0.30	76.1 129.4	1.28	119.7	0.83
Total FTEs		213.0	746.0	0.29	437.0		129.4	1.65	166.1	1.28
FTEs per 100 Patient Census (A Administrators	djusted)	88.8	12.3	7.22	13.2	6.74	29.9	2.97	7.6	11.63
Nurses, Licensed		120.8	163.8	0.74	167.9	0.74	199.9	0.60	7.0	1.69
Ancillary Nursing Personnel		57.2	30.0	1.91	26.5	2.15	30.4	1.88	9.5	6.02
All Other Personnel		235.7	318.6	0.74	26.5 347.5	0.68	30.4 396.6	0.59	228.3	1.03
Total FTEs		502.4	524.6	0.74	547.5 555.1	0.00	656.8	0.39	316.8	1.03
		Contract with:	324.0		care-certified Sv					1.39
Total Hospital: Beds Set Up & Staffed	13	Health Maintenance			verage Beds Use		2	<b>Newborn</b> Bassi	Nursery:	4
Discharges	254		No		verage beds ose ischarges	<del>s</del> u	64	Total		76
	25 <del>4</del> 1,161	Organization (HMO)	1		ischarges ipatient Days		783		orn Days	76 181
inpatient Days	1,101	Preferred Provider	No	"	ipalietit Days		100	INEMD	oni Days	101

## 102 Osceola Medical Center

Osceola, WI 54020

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	2	8	311	943	32.3%	2.6	3.0
Orthopedic	5	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	5	0	0	0	0.0%	0.0	0.0
Hospice	5	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	5	0	0	0	0.0%	0.0	0.0
Obstetrics	1	4	100	184	12.6%	0.5	1.8
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	1	15	34	9.3%	0.1	2.3
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	36	2	37.6	Surgical Personnel		3	1	3.7
Physicians & Dentists	1	0	1.0	Radiological Services Personnel		2	6	6.5
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		0	0	0.0
Dental Hygienists	0	0	0.0	Occupational Therapists		2	0	2.0
Registered Nurses	24	27	40.7	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		3	2	4.5
Licensed Practical Nurses	1	5	4.3	Physical Therapy Assistants/Aides		2	0	2.0
Ancillary Nursing Personnel	19	10	24.2	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		1	2	1.9
Nurse Practitioners	6	2	6.3	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		15	16	22.3
Health Info Mgmt-Administrators/Technicians	10	0	10.0	All Other Personnel		23	19	29.7
Pharmacy Personnel	4	9	9.2					
Clinical Laboratory Personnel	2	9	7.0		Total	154	110	213.0

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 102 Osceola Medical Center

Osceola, WI 54020			All GMS Hos	spitals	Analysis Ar	ea	Volume G	roup	FY 2023 vs	s. 2022
					5A		2			
Selected Financial Statistics		FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total										
Medicare	\$38,312,133	43.2%	48.2%	0.90	51.7%	0.84	47.8%	0.91	39.9%	1.08
Medical Assistance	\$10,447,320	11.8%	14.2%	0.83	12.2%	0.97	12.9%	0.92	14.2%	0.83
Commercial	\$39,213,516	44.3%	32.4%	1.37	31.5%	1.40	35.2%	1.26	42.8%	1.03
All Other	\$637,203	0.7%	5.2%	0.14	4.7%	0.15	4.2%	0.17	3.1%	0.23
Deductions as % of Total Gro										
Medicare	\$13,719,451	15.5%	37.1%	0.42	34.8%	0.44	28.9%	0.54	24.3%	0.64
Medical Assistance	\$3,741,152	4.2%	11.2%	0.38	8.8%	0.48	8.0%	0.53	9.1%	0.46
Commercial	\$14,042,234	15.8%	14.9%	1.06	10.5%	1.51	13.7%	1.16	15.9%	1.00
Charity Care	\$457,912	0.5%	0.7%	0.71	0.4%	1.37	0.6%	0.91	0.5%	0.95
Bad Debt	\$1,020,626	1.2%	0.8%	1.36	1.1%	1.01	0.8%	1.40	1.7%	0.67
All Other	\$228,180	0.3%	3.1%	0.08	3.0%	0.08	5.2%	0.05	1.8%	0.15
Total Deductions	\$33,209,556	37.5%	67.9%	0.55	58.7%	0.64	57.3%	0.65	53.2%	0.70
Other Revenue & Net Gains of	r Losses									
Other Revenue as % of Tota	al Revenue	2.9%	6.4%	0.45	4.2%	0.68	2.9%	0.97	3.3%	0.85
Net Gains/Losses as % of N		19.6%	11.1%	1.77	33.8%	0.58	7.9%	2.49	N/A	N/A
Expenses as % of Total Expe										
Salary/Fringe Benefits	\$21,715,439	44.0%	41.6%	1.06	48.8%	0.90	41.9%	1.05	40.6%	1.09
Supplies & Services	\$25,867,839	52.4%	52.7%	1.00	46.5%	1.13	51.7%	1.01	55.2%	0.95
Capital Component	\$1,760,707	3.6%	5.7%	0.62	4.7%	0.76	6.4%	0.56	4.2%	0.85
Fiscal Statistics	•									
Operating Margin (%)		13.5%	6.4%	2.12	4.9%	2.76	12.9%	1.04	10.3%	1.30
Total Hospital Net Income (	%)	16.2%	7.1%	2.28	7.2%	2.26	13.9%	1.17	10.0%	1.62
Return on Equity (%)		14.9%	3.1%	4.87	1.3%	11.42	1.2%	12.72	9.2%	1.62
Current Ratio		6.3	2.9	2.20	1.1	5.62	1.0	6.37	5.8	1.10
Days in Net Patient Account	s Receivable	56.4	85.9	0.66	210.1	0.27	442.3	0.13	63.8	0.88
Average Payment Period		53.3	125.5	0.42	460.7	0.12	1183.6	0.05	53.6	0.99
Equity Financing (%)		0.0%	57.8%	N/A	38.6%	N/A	33.2%	N/A	71.6%	N/A
Long-Term Debt to Equity R	atio	0.0	0.4	N/A	0.9	N/A	1.2	N/A	0.2	N/A
Times Interest Earned		42.3	12.0	3.51	22.9	1.84	46.5	0.91	16.4	2.57
Total Asset Turnover		0.9	0.4	2.08	0.2	5.02	0.1	10.63	0.9	0.97
Average Age of Plant (Years	s)	14.2	19.6	0.73	56.0	0.25	99.6	0.14	15.2	0.93
Increase (Decrease) Total N	let Patient Revenue	12.3%	3.9%	3.11	7.4%	1.66	20.1%	0.61	6.2%	1.99
Outpatient Gross Revenue (	(% of Total GPR)	90.3%	67.6%	1.34	76.6%	1.18	85.5%	1.06	94.1%	0.96
Net Revenue Statistics										
Inpatient Net Revenue per [	Discharge	\$16,947	\$19,469	0.87	\$17,024	1.00	\$16,973	1.00	\$10,531	1.61
Inpatient Net Revenue per [		\$2,385	\$3,859	0.62	\$3,633	0.66	\$3,576	0.67	\$2,908	0.82
Outpatient Net Revenue per	Visit	\$1,471	\$875	1.68	\$979	1.50	\$948	1.55	\$1,222	1.20
Income Stat	ement		As	sets		:	Liabili	ities & Fun	d Balances	
Gross Patient Revenue (GPR)	\$88,610,171	Cash & Ca	sh Equivalents		\$34,149,443	Curre	ent Liabilities			3,994,827
Less Deductions	\$33,209,556		Receivables		\$8,563,843		-Term Debt			,894,829
Net Patient Revenue	\$55,400,615	Other Rece			\$0		· Liabilities			,246,172
Plus Other Revenue	\$1,626,760				, -		ototal			,135,828
Total Revenue	\$57,027,376	Land, Build	lings & Equipmen	nt (Net)	\$18,454,713				,	. ,
Less Expenses	\$49,343,985	Other Asse		` '	\$2,967,829		stricted Fund Ba	alance		\$0
Non-Operating Gains/Losses	\$1,876,468	:			. , , , .		icted Fund Bala			\$0
Net Income	\$9,559,859	Total Asset	S		\$64,135,828	Total	Liabilities & Fur	nd Balance	\$64	1,135,828
	, , , , , , , , , , , , , , , , , , , ,				, , , , , , , , , , , , , , , , , , , ,				7.0	,,-

## 103 Ascension NE Wisconsin - Mercy Campus

500 S Oakwood Rd Oshkosh, WI 54904 920-223-0501 Fiscal Year: Type:

Control:

07/01 to 06/30 GMS

General Medical & Surgical

Religious Organization

County: Analysis Area: Winnebago

nalysis Area: Lake Winnebago (3)

Volume Group:

		All GMS Ho	spitals	Analysis 3	Area	Volume G 5	roup	FY 2023 vs	. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	124.1%	61.5%	2.02	60.2%	2.06	54.8%	2.27	40.4%	3.07
Obstetrics	38.6%	41.1%	0.94	34.1%	0.05	34.5%	1.12	17.5%	2.21
Pediatrics	0.0%	67.0%	N/A	39.5%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	103.6%	61.6%	1.68	57.4%	1.80	59.6%	1.74	42.9%	2.42
Average Census (Patients)									
Adult Medical-Surgical	21.1	24.9	0.85	23.5	0.90	15.8	1.33	25.4	0.83
Obstetrics	1.5	5.0	0.31	4.7	0.33	2.9	0.53	2.4	0.63
Pediatrics	0.0	1.7	N/A	0.5	N/A	0.0	N/A	0.0	N/A
Total Hospital	41.4	44.9	0.92	34.4	1.20	29.6	1.40	47.2	0.88
Average Length of Stay (Days)									
Adult Medical-Surgical	4.4	4.5	0.97	4.0	1.09	4.2	1.06	4.9	0.90
Obstetrics	2.1	2.4	0.86	2.4	0.89	2.3	0.91	2.1	0.98
Pediatrics	0.0	3.8	N/A	3.3	N/A	0.0	N/A	0.0	N/A
Total Hospital	4.6	4.9	0.96	4.2	1.11	4.4	1.06	5.1	0.91
Surgical Operations									
Inpatient	582	989	0.59	966	0.60	409	1.42	635	0.92
Outpatient	4,547	4,208	1.08	5,983	0.76	2,735	1.66	4,902	0.93
Inpatient as % of All Surgeries	11.3%	19.0%	0.60	13.9%	0.82	13.0%	0.87	11.5%	0.99
Outpatient Visits									
Non-Emergency Visits	99,981	131,799	0.76	87,094	1.15	92,528	1.08	123,709	0.81
Emergency Visits	14,680	16,822	0.87	15,140	0.97	17,976	0.82	14,674	1.00
Full-Time Equivalents (FTEs)									
Administrators	10.6	17.5	0.61	11.2	0.95	12.7	0.84	10.6	1.00
Nurses, Licensed	129.9	232.9	0.56	165.8	0.78	137.2	0.95	145.4	0.89
Ancillary Nursing Personnel	32.8	42.6	0.77	14.8	2.22	29.9	1.10	3.6	9.00
All Other Personnel	112.7	453.0	0.25	252.7	0.45	239.1	0.47	159.9	0.70
Total FTEs	286.0	746.0	0.38	444.5	0.64	418.9	0.68	319.6	0.90
FTEs per 100 Patient Census (Adjusted)									
Administrators	7.5	12.3	0.61	9.5	0.80	10.9	0.69	7.0	1.07
Nurses, Licensed	91.9	163.8	0.56	140.0	0.66	117.7	0.78	96.0	0.96
Ancillary Nursing Personnel	23.2	30.0	0.78	12.5	1.86	25.6	0.91	2.4	9.65
All Other Personnel	79.8	318.6	0.25	213.4	0.37	205.0	0.39	105.6	0.76
Total FTEs	202.5	524.6	0.39	375.4	0.54	359.2	0.56	211.0	0.96
Total Hassital	Camtua atitla.			aana aantifiad C	i.a. Dada.		Marris		

lotal Hospital:	
Beds Set Up & Staffed	40
Discharges	3,260
Inpatient Days	15,123

Contract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

Medicare-certified Swing Beds:
Average Beds Used
Yes
Discharges
Inpatient Days
Yes

Newborn Nursery:

0 Bassinets 0
0 Total Births 223
0 Newborn Days 347

# 103 Ascension NE Wisconsin - Mercy Campus

Oshkosh, WI 54904

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	17	1,745	7,702	124.1%	21.1	4.4
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	1	7	135	1,976	77.3%	5.4	14.6
Hospice	5	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	2	0	0	0	0.0%	0.0	0.0
Pediatric, acute	3	0	0	0	0.0%	0.0	0.0
Obstetrics	1	4	269	563	38.6%	1.5	2.1
Psychiatric	1	9	718	2,726	83.0%	7.5	3.8
Alcoholism/chemical dependency	2	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0
Burn Care	3	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	2	3	393	2,156	196.9%	5.9	5.5
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	2	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	10	1	10.6	Surgical Personnel		10	3	10.6
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		14	17	23.5
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		2	6	4.2
Dental Hygienists	0	0	0.0	Occupational Therapists		2	8	4.5
Registered Nurses	90	73	128.3	Occupational Therapy Assistants/Aides		0	2	0.6
Certified Nurse Midwives	0	0	0.0	Physical Therapists		3	2	3.6
Licensed Practical Nurses	1	1	1.5	Physical Therapy Assistants/Aides		2	0	2.0
Ancillary Nursing Personnel	25	39	32.8	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		1	3	1.5
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		21	4	21.3
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		18	9	21.8
Pharmacy Personnel	13	2	13.0					
Clinical Laboratory Personnel	0	0	0.0		Total	217	172	286.0

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 103 Ascension NE Wisconsin - Mercy Campus

Oshkosh, WI 54904			All GMS Hos	spitals	Analysis Are	а	Volume Gr	oup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	3 Value	Ratio	5 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$127,067,913	52.6%	48.2%	1.09	49.9%	1.06	51.3%	1.02	50.7%	1.04
Medical Assistance	\$29,549,735	12.2%	14.2%	0.86	11.2%	1.09	15.3%	0.80	12.8%	0.95
Commercial	\$78,815,209	32.6%	32.4%	1.01	35.7%	0.91	29.5%	1.11	30.8%	1.06
All Other	\$6,020,997	2.5%	5.2%	0.48	3.1%	0.79	3.8%	0.65	5.6%	0.44
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$89,672,346	37.1%	37.1%	1.00	36.8%	1.01	39.7%	0.94	35.3%	1.05
Medical Assistance	\$19,289,967	8.0%	11.2%	0.71	8.8%	0.91	12.1%	0.66	8.9%	0.89
Commercial	\$36,310,246	15.0%	14.9%	1.01	16.3%	0.92	13.1%	1.15	13.1%	1.15
Charity Care	\$2,044,117	0.8%	0.7%	1.16	0.8%	1.09	0.8%	1.04	0.8%	1.01
Bad Debt	\$2,268,565	0.9%	0.8%	1.11	0.7%	1.27	1.2%	0.79	1.3%	0.70
All Other	\$7,877,252	3.3%	3.1%	1.04	1.8%	1.82	2.2%	1.46	5.0%	0.65
Total Deductions	\$157,462,493	65.2%	67.9%	0.96	65.2%	1.00	69.2%	0.94	64.5%	1.01
Other Revenue & Net Gains of					<del></del>		<del></del>			
Other Revenue as % of Total		6.5%	6.4%	1.01	2.4%	2.65	3.8%	1.69	1.4%	4.65
Net Gains/Losses as % of N		0.8%	11.1%	0.07	16.2%	0.05	15.2%	0.05	N/A	N/A
Expenses as % of Total Expe					<del></del>		<del></del>			
Salary/Fringe Benefits	\$32,618,477	34.2%	41.6%	0.82	38.2%	0.89	40.1%	0.85	36.6%	0.93
Supplies & Services	\$58,027,952	60.8%	52.7%	1.15	56.2%	1.08	54.4%	1.12	58.2%	1.04
Capital Component	\$4,823,157;	5.1%	5.7%	0.88	5.6%	0.89	5.5%	0.92	5.2%	0.96
Fiscal Statistics	ψ1,020,1011									
Operating Margin (%)		-6.3%	6.4%	N/A	11.1%	N/A	5.0%	N/A	-5.6%	1.13
Total Hospital Net Income (9	%)	-6.3%	7.1%	N/A	13.0%	N/A	5.8%	N/A	-5.4%	1.17
Return on Equity (%)	,,,,	-5.5%	3.1%	N/A	9.2%	N/A	2.3%	N/A	-4.8%	1.17
Current Ratio		5.1	2.9	1.78	27.3	0.19	2.8	1.82	3.6	1.43
Days in Net Patient Account	s Receivable	50.7	85.9	0.59	50.2	1.01	86.5	0.59	47.3	1.43
Average Payment Period	3 Neceivable	21.8	125.5	0.33	13.9	1.56	128.9	0.33	28.1	0.78
Equity Financing (%)		85.1%	57.8%	1.47	94.3%	0.90	62.5%	1.36	84.6%	1.01
Long-Term Debt to Equity R	atio	0.0	0.4	N/A	0.0	N/A	0.3	N/A	0.0	N/A
Times Interest Earned	allo	0.0	12.0	N/A	761.1	N/A	12.9	N/A	0.0	N/A
Total Asset Turnover		0.9	0.4	2.04	0.7	1.25	0.4	2.21	0.9	0.98
Average Age of Plant (Years	. \	10.3	19.6	0.52	8.8	1.23	21.5	0.48	9.4	1.09
Increase (Decrease) Total N		-8.3%	3.9%	0.32 N/A	5.6%	N/A	0.2%	0.46 N/A	3.1%	N/A
					71.7%					
Outpatient Gross Revenue (	% of Total GPR)	69.3%	67.6%	1.03	11.7%	0.97	74.2%	0.93	69.0%	1.00
Net Revenue Statistics	Nigoborgo	¢40.056	¢40.460	0.50	¢40 446	0.77	¢40 E04	0.00	¢44_004	0.01
Inpatient Net Revenue per D		\$10,056	\$19,469	0.52	\$13,116	0.77	\$12,524	0.80	\$11,094	0.91
Inpatient Net Revenue per D		\$2,070	\$3,859	0.54	\$3,156	0.66	\$2,770	0.75	\$2,182	0.95
Outpatient Net Revenue per		\$466	\$875	0.53	\$911	0.51	\$766	0.61	\$416	1.12
Income Stat				sets	<b>.</b>			ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$241,453,853		sh Equivalents		\$14,471		nt Liabilities		\$5	,451,283
Less Deductions	\$157,462,493		Receivables		\$11,663,200		Term Debt			\$0
Net Patient Revenue	\$83,991,360	Other Rece	eivables		\$607,364		Liabilities			,906,133
Plus Other Revenue	\$5,827,993				<b></b>	Sub	total		\$15	5,357,416
Total Revenue	\$89,819,354		lings & Equipmen	it (Net)	\$71,444,791	1				
Less Expenses	\$95,469,586	Other Asse	ts		\$19,539,507		stricted Fund Ba		\$87	7,911,916
Non-Operating Gains/Losses	-\$45,000	:					icted Fund Balaı			\$0
Net Income	-\$5,695,231	Total Asset	S		\$103,269,333	Total	Liabilities & Fun	d Balance	\$103	3,269,332

## 303 Aurora Medical Center - Oshkosh

855 N Westhaven Drive Oshkosh, WI 54904 920-456-6000

Inpatient Days

14,528

Preferred Provider

Organization (PPO)

Fiscal Year: 01/01 to 12/31

Type: GMS

General Medical & Surgical

County: Analysis Area: Winnebago Lake Winnebago (3)

Volume Group: 6

Control:	Other Not-For-Profit
----------	----------------------

			•						
		All GMS Ho	spitals	Analysis	Area	Volume G	roup	FY 2023 vs. 2022	
		1. <del>.</del>		3		6	'		
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	52.0%	61.5%	0.85	60.2%	0.87	62.5%	0.83	54.6%	0.95
Obstetrics	37.4%	41.1%	0.91	34.1%	0.13	35.5%	1.05	32.7%	1.14
Pediatrics	0.0%	67.0%	N/A	39.5%	N/A	90.3%	N/A	0.0%	N/A
Total Hospital	48.0%	61.6%	0.78	57.4%	0.84	61.3%	0.78	49.9%	0.96
Average Census (Patients)									
Adult Medical-Surgical	27.1	24.9	1.09	23.5	1.15	27.9	0.97	26.2	1.03
Obstetrics	4.5	5.0	0.90	4.7	0.95	4.2	1.07	3.9	1.14
Pediatrics	0.0	1.7	N/A	0.5	N/A	3.6	N/A	0.0	N/A
Total Hospital	39.8	44.9	0.89	34.4	1.16	54.3	0.73	39.4	1.01
Average Length of Stay (Days)									
Adult Medical-Surgical	4.0	4.5	0.88	4.0	0.99	4.4	0.90	4.2	0.95
Obstetrics	2.1	2.4	0.86	2.4	0.88	2.4	0.87	2.0	1.06
Pediatrics	0.0	3.8	N/A	3.3	N/A	3.4	N/A	0.0	N/A
Total Hospital	4.0	4.9	0.82	4.2	0.94	4.7	0.84	4.2	0.95
Surgical Operations									
Inpatient	1,032	989	1.04	966	1.07	1,120	0.92	926	1.11
Outpatient	5,489	4,208	1.30	5,983	0.92	5,321	1.03	5,201	1.06
Inpatient as % of All Surgeries	15.8%	19.0%	0.83	13.9%	1.14	17.4%	0.91	15.1%	1.05
Outpatient Visits									
Non-Emergency Visits	167,533	131,799	1.27	87,094	1.92	201,183	0.83	162,121	1.03
Emergency Visits	27,833	16,822	1.65	15,140	1.84	23,507	1.18	25,673	1.08
Full-Time Equivalents (FTEs)									
Administrators	15.0	17.5	0.86	11.2	1.34	18.1	0.83	13.0	1.15
Nurses, Licensed	456.7	232.9	1.96	165.8	2.75	312.2	1.46	392.5	1.16
Ancillary Nursing Personnel	61.5	42.6	1.44	14.8	4.17	44.9	1.37	53.3	1.16
All Other Personnel	747.4	453.0	1.65	252.7	2.96	592.5	1.26	794.5	0.94
Total FTEs	1,280.6	746.0	1.72	444.5	2.88	967.7	1.32	1,253.3	1.02
FTEs per 100 Patient Census (Adjusted									
Administrators	7.2	12.3	0.59	9.5	0.76	9.7	0.74	6.1	1.19
Nurses, Licensed	219.5	163.8	1.34	140.0	1.57	167.7	1.31	183.0	1.20
Ancillary Nursing Personnel	29.6	30.0	0.99	12.5	2.37	24.1	1.23	24.8	1.19
All Other Personnel	359.2	318.6	1.13	213.4	1.68	318.3	1.13	370.4	0.97
Total FTEs	615.5	524.6	1.17	375.4	1.64	519.9	1.18	584.2	1.05
Total Hospital:	Contract with:			care-certified S			Newborn		
Beds Set Up & Staffed 83	Health Maintenance	Yes		verage Beds Us	ed	0	Bassir		12
Discharges 3,671	Organization (HMO)	163		ischarges		0	Total E		762

Yes

Inpatient Days

0

Newborn Days

1,189

#### 303 Aurora Medical Center - Oshkosh

Oshkosh, WI 54904

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	52	2,474	9,878	52.0%	27.1	4.0
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	12	785	1,638	37.4%	4.5	2.1
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	12	378	2,167	49.5%	5.9	5.7
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	1	7	74	845	33.1%	2.3	11.4
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0_	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	15	0	15.0	Surgical Personnel	23	5	27.2
Physicians & Dentists	70	30	81.0	Radiological Services Personnel	46	36	64.3
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	11	5	13.1
Dental Hygienists	0	0	0.0	Occupational Therapists	4	6	7.9
Registered Nurses	252	173	343.9	Occupational Therapy Assistants/Aides	1	2	1.0
Certified Nurse Midwives	4	1	4.0	Physical Therapists	14	7	17.9
Licensed Practical Nurses	26	24	38.8	Physical Therapy Assistants/Aides	4	4	5.6
Ancillary Nursing Personnel	32	79	61.5	Recreational Therapists	0	0	0.0
Physician Assistants	15	2	15.9	Dietitians & Nutritionists	1	3	2.3
Nurse Practitioners	39	15	49.1	Psychologists	0	0	0.0
Certified Registered Nurse Anesthetists	8	9	9.9	Social Workers	5	5	6.0
Clinical Nurse Specialists	9	2	10.9	All Other Health Professionals	76	29	89.9
Health Info Mgmt-Administrators/Technicians	37	4	39.6	All Other Personnel	187	96	225.8
Pharmacy Personnel	29	16	31.6				
Clinical Laboratory Personnel	26	11	29.9		Total 1,003	593	1,280.6

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 303 Aurora Medical Center - Oshkosh

Oshkosh, WI 54904			All GMS Ho	spitals	Analysis Are	а	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	3 Value	Ratio	6 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$405,363,333	48.7%	48.2%	1.01	49.9%	0.98	44.9%	1.08	47.7%	1.02
Medical Assistance	\$114,432,967	13.7%	14.2%	0.97	11.2%	1.22	18.0%	0.76	13.3%	1.03
Commercial	\$267,767,038	32.1%	32.4%	0.99	35.7%	0.90	32.5%	0.99	33.0%	0.98
All Other	\$45,487,969	5.5%	5.2%	1.04	3.1%	1.74	4.6%	1.20	6.0%	0.91
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$327,096,320	39.3%	37.1%	1.06	36.8%	1.07	35.8%	1.10	38.5%	1.02
Medical Assistance	\$98,237,809	11.8%	11.2%	1.05	8.8%	1.34	14.0%	0.84	11.2%	1.05
Commercial	\$128,001,877	15.4%	14.9%	1.03	16.3%	0.94	13.9%	1.11	14.8%	1.04
Charity Care	\$5,693,552	0.7%	0.7%	0.94	0.8%	0.88	0.5%	1.28	0.7%	1.03
Bad Debt	\$6,677,054	0.8%	0.8%	0.95	0.7%	1.08	0.8%	0.96	0.9%	0.87
All Other	\$26,503,717	3.2%	3.1%	1.02	1.8%	1.78	2.9%	1.10	3.8%	0.83
Total Deductions	\$592,210,329	71.1%	67.9%	1.05	65.2%	1.09	67.9%	1.05	69.9%	1.02
Other Revenue & Net Gains o										
Other Revenue as % of Total		3.0%	6.4%	0.46	2.4%	1.21	6.1%	0.48	1.9%	1.53
Net Gains/Losses as % of N		0.2%	11.1%	0.02	16.2%	0.02	10.0%	0.02	N/A	N/A
Expenses as % of Total Expenses					· · · · · · · · · · · · · · · · · · ·					
Salary/Fringe Benefits	\$65,029,418	33.2%	41.6%	0.80	38.2%	0.87	43.9%	0.75	33.6%	0.99
Supplies & Services	\$124,328,714	63.4%	52.7%	1.20	56.2%	1.13	49.1%	1.29	61.7%	1.03
Capital Component	\$6,765,557	3.4%	5.7%	0.60	5.6%	0.61	6.9%	0.50	4.7%	0.73
Fiscal Statistics									1 17 . 17	
Operating Margin (%)		21.0%	6.4%	3.29	11.1%	1.89	7.1%	2.95	19.5%	1.07
Total Hospital Net Income (9	<b>%</b> )	21.0%	7.1%	2.96	13.0%	1.62	7.8%	2.68	19.5%	1.08
Return on Equity (%)		9.7%	3.1%	3.16	9.2%	1.05	2.1%	4.59	8.7%	1.10
Current Ratio		25.1	2.9	8.72	27.3	0.92	2.2	11.35	28.2	0.89
Days in Net Patient Account	s Receivable	53.4	85.9	0.62	50.2	1.07	119.9	0.45	53.8	0.99
Average Payment Period		30.5	125.5	0.24	13.9	2.19	229.7	0.13	29.6	1.03
Equity Financing (%)		96.6%	57.8%	1.67	94.3%	1.02	53.3%	1.81	93.0%	1.04
Long-Term Debt to Equity R	atio	0.0	0.4	N/A	0.0	N/A	0.5	N/A	0.0	N/A
Times Interest Earned		161.5	12.0	13.42	761.1	0.21	9.1	17.80	24.4	6.61
Total Asset Turnover		0.5	0.4	1.07	0.7	0.66	0.3	1.72	0.4	1.02
Average Age of Plant (Years	:)	12.7	19.6	0.65	8.8	1.45	25.3	0.50	11.4	1.11
Increase (Decrease) Total N		8.4%	3.9%	2.12	5.6%	1.49	4.1%	2.04	2.5%	3.40
Outpatient Gross Revenue (		81.8%	67.6%	1.21	71.7%	1.14	71.5%	1.14	80.7%	1.01
Net Revenue Statistics	70 OI 10tal OI 11)	01.070	07.070			!!!7	1			
Inpatient Net Revenue per D	)ischarge	\$15,207	\$19,469	0.78	\$13,116	1.16	\$18,306	0.83	\$15,419	0.99
Inpatient Net Revenue per D		\$4,042	\$3,859	1.05	\$3,156	1.28	\$3,976	1.02	\$3,523	1.15
Outpatient Net Revenue per		\$981	\$875	1.12	\$911	1.08	\$752	1.31	\$937	1.05
		;		-	ΨΟΤΙ	;				1.00
Income State		Assets Cash & Cash Equivalents		sets	<b>\$256,022,544</b>	Curro		ties & Fun	d Balances	000 000
Gross Patient Revenue (GPR)	\$833,051,307		•		\$356,922,541		nt Liabilities		φισ	5,866,688
Less Deductions	\$592,210,329		Receivables		\$35,264,295		Term Debt		<sub>ው</sub> ር	\$0 359.736
Net Patient Revenue	\$240,840,978	Other Rece	Other Receivables		-\$2,324,428		Liabilities			2,358,726
Plus Other Revenue	\$7,320,955	land Duile	lingo O Faulinasas	ot (NIat)	¢440.2E7.444	Sub	total		\$18	3,225,414
Total Revenue	\$248,161,931		lings & Equipmer	it (ivet)	\$140,357,411	Hores	stricted Fund Da	lanco	<b>ቀ</b> ደብር	105 044
Less Expenses	\$196,123,689	Other Asse	ะเร		\$10,191,539		stricted Fund Bala		\$522	2,185,944
Non-Operating Gains/Losses	\$127,908	Tatal Asset	_		ФЕ 40 444 OEO		icted Fund Bala		ФГ 47	\$0
Net Income	\$52,166,150	Total Asset	S		\$540,411,358	iotal	Liabilities & Fun	a Balance	\$540	0,411,358

## 104 Mayo Clinic Health System - Oakridge in Osseo

13025 Eighth Street, PO Box 70

Osseo, WI 54758

Discharges

Inpatient Days

715-597-3121

232

691

Fiscal Year: 01/01 to 12/31

Control:

Type: GMS

Critical Access Hospital Other Not-For-Profit

County: Analysis Area: Trempealeau Southwestern (5B)

Volume Group:

		All GMS Hospitals Analysis Area 5B		Volume G	Volume Group 1		s. 2022		
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	14.6%	61.5%	0.24	47.2%	0.31	13.7%	1.06	10.3%	1.41
Obstetrics	0.0%	41.1%	N/A	53.6%	N/A	0.0%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	32.3%	N/A	95.3%	N/A	0.0%	N/A
Total Hospital	14.6%	61.6%	0.24	51.9%	0.28	19.0%	0.77	10.3%	1.41
Average Census (Patients)									
Adult Medical-Surgical	1.9	24.9	0.08	17.2	0.11	1.7	1.12	1.2	1.53
Obstetrics	0.0	5.0	N/A	4.4	N/A	0.0	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	0.6	N/A	0.3	N/A	0.0	N/A
Total Hospital	1.9	44.9	0.04	28.6	0.07	2.5	0.77	1.2	1.53
Average Length of Stay (Days)									
Adult Medical-Surgical	3.0	4.5	0.65	3.7	0.81	3.5	0.86	3.3	0.91
Obstetrics	0.0	2.4	N/A	2.0	N/A	0.0	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	2.4	N/A	3.2	N/A	0.0	N/A
Total Hospital	3.0	4.9	0.61	4.2	0.71	4.4	0.67	3.3	0.91
Surgical Operations									
Inpatient	0	989	N/A	840	N/A	63	N/A	0	N/A
Outpatient	0	4,208	N/A	3,492	N/A	1,640	N/A	0	N/A
Inpatient as % of All Surgeries	0.0%	19.0%	N/A	19.4%	N/A	3.7%	N/A	0.0%	N/A
Outpatient Visits									
Non-Emergency Visits	33,902	131,799	0.26	137,645	0.25	15,186	2.23	30,615	1.11
Emergency Visits	3,842	16,822	0.23	15,585	0.25	3,910	0.98	3,225	1.19
Full-Time Equivalents (FTEs)									
Administrators	0.0	17.5	N/A	13.0	N/A	1.9	N/A	1.0	0.00
Nurses, Licensed	44.9	232.9	0.19	152.9	0.29	31.3	1.43	40.4	1.11
Ancillary Nursing Personnel	11.2	42.6	0.26	23.1	0.48	6.3	1.78	10.3	1.09
All Other Personnel	84.3	453.0	0.19	424.9	0.20	60.7	1.39	64.6	1.30
Total FTEs	140.3	746.0	0.19	613.9	0.23	100.2	1.40	116.3	1.21
FTEs per 100 Patient Census (Adjusted)									
Administrators	0.0	12.3	N/A	7.6	N/A	12.8	N/A	17.4	0.00
Nurses, Licensed	479.1	163.8	2.93	89.3	5.36	213.7	2.24	702.1	0.68
Ancillary Nursing Personnel	119.9	30.0	4.00	13.5	8.86	43.1	2.78	179.0	0.67
All Other Personnel	899.9	318.6	2.82	248.3	3.62	414.9	2.17	1,123.0	0.80
Total FTEs	1,498.9	524.6	2.86	358.8	4.18	684.6	2.19	2,021.5	0.74
Total Hospital:	Contract with:			care-certified S				Nursery:	
Beds Set Up & Staffed 13	Health Maintenance	. Yes	Α	verage Beds Us	ed	7	Bassi	nets	0

Yes

Yes

Discharges

Inpatient Days

215

2,718

**Total Births** 

Newborn Days

0

0

Organization (HMO)

Organization (PPO)

Preferred Provider

# 104 Mayo Clinic Health System - Oakridge in Osseo

Osseo, WI 54758

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	13	232	691	14.6%	1.9	3.0
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	3	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	2	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	0	0	0.0	Surgical Personnel	0	0	0.0
Physicians & Dentists	8	4	9.8	Radiological Services Personnel	3	5	6.0
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	3	8	6.5
Dental Hygienists	0	0	0.0	Occupational Therapists	2	0	2.0
Registered Nurses	11	41	35.8	Occupational Therapy Assistants/Aides	0	1	0.1
Certified Nurse Midwives	0	0	0.0	Physical Therapists	3	1	3.2
Licensed Practical Nurses	2	5	4.8	Physical Therapy Assistants/Aides	1	5	3.0
Ancillary Nursing Personnel	0	20	11.2	Recreational Therapists	0	0	0.0
Physician Assistants	4	3	5.8	Dietitians & Nutritionists	0	0	0.0
Nurse Practitioners	4	1	4.2	Psychologists	0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers	0	1	0.3
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals	5	4	7.5
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel	20	5	24.4
Pharmacy Personnel	0	12	4.3				
Clinical Laboratory Personnel	4	9	10.4	Т	otal 71	125	140.3

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

# 104 Mayo Clinic Health System - Oakridge in Osseo

Osseo, WI 54758	- Cakinge in Osseo		All GMS Hospitals		Analysis Are	ea	Volume Gro		roup FY 2023 vs.	
Selected Financial Statistics		FY 2023	Value	Ratio	5B Value	Ratio	1 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue								-	
Medicare	\$31,695,717	57.1%	48.2%	1.18	47.0%	1.22	44.4%	1.29	53.9%	1.06
Medical Assistance	\$6,692,584	12.1%	14.2%	0.85	10.2%	1.18	14.1%	0.85	13.4%	0.90
Commercial	\$14,622,579	26.3%	32.4%	0.81	34.4%	0.77	37.2%	0.71	29.1%	0.91
All Other	\$2,500,821	4.5%	5.2%	0.86	8.4%	0.53	4.3%	1.06	3.6%	1.24
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$13,703,994	24.7%	37.1%	0.67	34.0%	0.73	25.2%	0.98	21.6%	1.14
Medical Assistance	\$4,128,152	7.4%	11.2%	0.66	8.1%	0.91	10.0%	0.74	8.5%	0.88
Commercial	\$3,523,013	6.3%	14.9%	0.43	15.7%	0.41	12.1%	0.53	7.8%	0.82
Charity Care	\$453,835	0.8%	0.7%	1.12	1.1%	0.75	0.3%	2.44	1.6%	0.51
Bad Debt	\$1,599,495	2.9%	0.8%	3.40	0.9%	3.19	0.8%	3.46	2.2%	1.33
All Other	\$914,163	1.6%	3.1%	0.53	6.3%	0.26	3.5%	0.48	1.4%	1.16
Total Deductions	\$24,322,652	43.8%	67.9%	0.65	66.1%	0.66	51.9%	0.84	43.1%	1.02
Other Revenue & Net Gains of										
Other Revenue as % of Tota		14.1%	6.4%	2.21	22.5%	0.63	3.9%	3.59	13.1%	1.08
Net Gains/Losses as % of N	let Income	0.0%	11.1%	N/A	110.0%	N/A	5.4%	N/A	0.0%	N/A
Expenses as % of Total Expe										
Salary/Fringe Benefits	\$18,025,256	52.9%	41.6%	1.27	54.1%	0.98	47.1%	1.12	53.9%	0.98
Supplies & Services	\$14,915,955	43.8%	52.7%	0.83	41.9%	1.05	43.9%	1.00	42.2%	1.04
Capital Component	\$1,112,538	3.3%	5.7%	0.57	4.0%	0.82	9.0%	0.36	4.0%	0.82
Fiscal Statistics										
Operating Margin (%)		6.3%	6.4%	0.98	-0.2%	N/A	7.7%	0.81	-2.2%	N/A
Total Hospital Net Income (9	%)	6.3%	7.1%	0.88	2.0%	3.13	8.1%	0.77	-2.2%	N/A
Return on Equity (%)		10.4%	3.1%	3.40	1.6%	6.43	8.5%	1.22	-4.2%	N/A
Current Ratio		44.7	2.9	15.56	31.1	1.44	2.4	18.51	8.8	5.07
Days in Net Patient Accounts Receivable		57.9	85.9	0.67	60.3	0.96	60.0	0.97	49.4	1.17
Average Payment Period		3.0	125.5	0.02	10.3	0.29	45.4	0.07	7.7	0.39
Equity Financing (%)		74.1%	57.8%	1.28	87.7%	0.84	37.9%	1.95	74.9%	0.99
Long-Term Debt to Equity R	atio	0.0	0.4	N/A	0.1	N/A	1.0	N/A	0.0	N/A
Times Interest Earned		0.0	12.0	N/A	12.7	N/A	7.3	N/A	-85.8	N/A
Total Asset Turnover		1.7	0.4	3.89	0.8	2.10	1.0	1.59	1.9	0.86
Average Age of Plant (Years	s)	14.3	19.6	0.73	10.0	1.43	5.6	2.54	13.4	1.06
Increase (Decrease) Total N	let Patient Revenue	15.9%	3.9%	4.02	-2.2%	N/A	7.6%	2.10	-2.7%	N/A
Outpatient Gross Revenue (	(% of Total GPR)	79.6%	67.6%	1.18	82.8%	0.96	83.4%	0.95	78.6%	1.01
Net Revenue Statistics										
Inpatient Net Revenue per [	Discharge	\$25,677	\$19,469	1.32	\$19,060	1.35	\$20,257	1.27	\$28,637	0.90
Inpatient Net Revenue per [	Day	\$3,203	\$3,859	0.83	\$4,078	0.79	\$3,306	0.97	\$2,655	1.21
Outpatient Net Revenue per	r Visit	\$541	\$875	0.62	\$880	0.61	\$992	0.55	\$516	1.05
Income Statement			As	ssets		:	Liabilities & Fund Balances			
Gross Patient Revenue (GPR)	\$55,511,701	Cash & Ca	sh Equivalents		\$706	Curre	ent Liabilities			\$272,216
Less Deductions	\$24,322,652	Net Patient Receivables			\$4,949,065		-Term Debt			\$0
Net Patient Revenue	\$31,189,049	Other Receivables		\$306,784		r Liabilities		\$5,399,201		
Plus Other Revenue	\$5,139,099	:					ototal			5,671,417
Total Revenue	\$36,328,148	Land, Build	lings & Equipmer	nt (Net)	\$9,674,016	:				
Less Expenses	\$34,053,749	Other Asse		. ,	\$6,946,617	Unre	stricted Fund Ba	lance	\$16	6,205,771
Non-Operating Gains/Losses	\$0	:				Restr	icted Fund Bala	nce		\$38,340
Net Income	\$2,274,399	Total Asset	S		\$21,877,188	Total	Liabilities & Fun	d Balance	\$2	1,877,188

## 106 Marshfield Medical Center - Park Falls

98 Sherry Avenue, PO Box 310

Park Falls, WI 54552

715-762-7505

Organization (PPO)

01/01 to 12/31 Fiscal Year:

Type: GMS

Control:

Critical Access Hospital Other Not-For-Profit

Analysis Area:

County:

Price Western Lake Superior (7)

Volume Group: 2

			All GMS Ho	spitals	Analysis /	Area	Volume G	roup	FY 2023 vs	s. 2022
					7		2			
Selected Utilization Statistics		FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)										
Adult Medical-Surgical		16.5%	61.5%	0.27	31.6%	0.52	19.5%	0.85	19.6%	0.84
Obstetrics		0.0%	41.1%	N/A	23.2%	N/A	12.6%	N/A	0.0%	N/A
Pediatrics		0.0%	67.0%	N/A	0.0%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital		16.5%	61.6%	0.27	33.6%	0.49	19.6%	0.84	19.6%	0.84
Average Census (Patients)										
Adult Medical-Surgical		4.1	24.9	0.17	6.2	0.66	2.6	1.59	4.9	0.84
Obstetrics		0.0	5.0	N/A	1.0	N/A	0.5	N/A	0.0	N/A
Pediatrics		0.0	1.7	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital		4.1	44.9	0.09	7.7	0.53	2.9	1.43	4.9	0.84
Average Length of Stay (Days)										
Adult Medical-Surgical		4.5	4.5	0.99	4.5	1.01	3.6	1.25	4.5	1.00
Obstetrics		0.0	2.4	N/A	2.2	N/A	1.8	N/A	0.0	N/A
Pediatrics		0.0	3.8	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital		4.5	4.9	0.93	4.7	0.96	3.2	1.40	4.5	1.00
Surgical Operations										
Inpatient		5	989	0.01	53	0.09	169	0.03	8	0.63
Outpatient		1,119	4,208	0.27	1,137	0.98	1,744	0.64	665	1.68
Inpatient as % of All Surgerie	s	0.4%	19.0%	0.02	4.4%	0.10	8.9%	0.05	1.2%	0.37
Outpatient Visits										
Non-Emergency Visits		29,172	131,799	0.22	38,279	0.76	28,500	1.02	25,299	1.15
Emergency Visits		4,395	16,822	0.26	7,241	0.61	5,439	0.81	4,554	0.97
Full-Time Equivalents (FTEs)						4.00	5.0			
Administrators		3.0	17.5	0.17	2.3	1.28	5.9	0.51	0.0	N/A
Nurses, Licensed		29.3	232.9	0.13	73.5	0.40	39.4	0.74	30.7	0.95
Ancillary Nursing Personnel		3.7	42.6	0.09	11.3	0.33	6.0	0.62	5.8	0.63
All Other Personnel		91.0	453.0	0.20	164.2	0.55	78.1	1.16	95.8	0.95
Total FTEs		126.9	746.0	0.17	251.4	0.51	129.4	0.98	132.4	0.96
FTEs per 100 Patient Census (A	Adjusted)	0.5	40.0	0.50	0.5	4.00	20.0	0.00	0.0	
Administrators		6.5	12.3	0.52	3.5	1.82	29.9	0.22	0.0	N/A
Nurses, Licensed		62.9	163.8	0.38	111.2	0.57	199.9	0.31	72.9	0.86
Ancillary Nursing Personnel		7.9	30.0	0.27	17.1	0.46	30.4	0.26	13.8	0.57
All Other Personnel		195.8	318.6	0.61	248.5	0.79	396.6	0.49	227.3	0.86
Total FTEs		273.1	524.6	0.52	380.3	0.72	656.8	0.42	314.0	0.87
Total Hospital:		Contract with:		•		Nursery:				
Beds Set Up & Staffed	25	Health Maintenance	Yes		verage Beds Use	ed	2	Bassii		0
Discharges	333	Organization (HMO)	163		ischarges		11	Total I		0
Inpatient Days	1,506	Preferred Provider	.,	Ir	patient Days		143	Newb	orn Days	0

Yes

# 106 Marshfield Medical Center - Park Falls

Park Falls, WI 54552

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	25	333	1,506	16.5%	4.1	4.5
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	5	0	0	0	0.0%	0.0	0.0
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5_	0	0_	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	3	0	3.0	Surgical Personnel	1	0	1.0
Physicians & Dentists	4	9	4.0	Radiological Services Personnel	8	1	8.7
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	0	0	0.0
Dental Hygienists	0	0	0.0	Occupational Therapists	1	1	1.8
Registered Nurses	20	14	28.3	Occupational Therapy Assistants/Aides	0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists	3	1	3.6
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides	0	0	0.0
Ancillary Nursing Personnel	1	9	3.7	Recreational Therapists	0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists	0	0	0.0
Nurse Practitioners	0	2	0.0	Psychologists	0	0	0.0
Certified Registered Nurse Anesthetists	1	0	1.0	Social Workers	0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals	6	12	12.8
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel	38	13	45.3
Pharmacy Personnel	2	2	2.5				
Clinical Laboratory Personnel	9	4	9.8	-	Total 98	69	126.9

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

### 106 Marshfield Medical Center - Park Falls

Park Falls, WI 54552			All GMS Ho	ospitals	Analysis A	rea	Volume G	Group	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	7 Value	Ratio	2 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$38,691,879	59.1%	48.2%	1.23	52.4%	1.13	47.8%	1.24	60.3%	0.98
Medical Assistance	\$7,804,039	11.9%	14.2%	0.84	16.1%	0.74	12.9%	0.93	12.8%	0.93
Commercial	\$14,631,676	22.3%	32.4%	0.69	25.8%	0.86	35.2%	0.64	21.3%	1.05
All Other	\$4,362,601	6.7%	5.2%	1.27	5.6%	1.19	4.2%	1.58	5.6%	1.19
Deductions as % of Total Gros	ss Patient Revenue									
Medicare	\$18,805,459	28.7%	37.1%	0.77	28.7%	1.00	28.9%	0.99	32.5%	0.88
Medical Assistance	\$6,248,938	9.5%	11.2%	0.85	11.1%	0.86	8.0%	1.19	8.3%	1.16
Commercial	\$4,773,960	7.3%	14.9%	0.49	5.9%	1.23	13.7%	0.53	4.6%	1.58
Charity Care	\$81,925	0.1%	0.7%	0.17	0.4%	0.31	0.6%	0.22	0.5%	0.24
Bad Debt	\$1,103,945	1.7%	0.8%	1.99	1.5%	1.13	0.8%	2.05	1.8%	0.95
All Other	\$2,602,850	4.0%	3.1%	1.27	2.7%	1.49	5.2%	0.76	2.9%	1.38
Total Deductions	\$33,617,077	51.3%	67.9%	0.76	50.3%	1.02	57.3%	0.90	50.5%	1.02
Other Revenue & Net Gains of										
Other Revenue as % of Tota		1.2%	6.4%	0.18	1.5%	0.76	2.9%	0.40	3.1%	0.37
Net Gains/Losses as % of N		0.0%	11.1%	N/A	27.6%	N/A	7.9%	N/A	4.4%	N/A
Expenses as % of Total Exper										
Salary/Fringe Benefits	\$13,810,932	49.1%	41.6%	1.18	49.7%	0.99	41.9%	1.17	48.6%	1.01
Supplies & Services	\$13,658,071	48.6%	52.7%	0.92	43.4%	1.12	51.7%	0.94	49.2%	0.99
Capital Component	\$654,948	2.3%	5.7%	0.41	6.9%	0.34	6.4%	0.36	2.3%	1.03
Fiscal Statistics										
Operating Margin (%)		12.8%	6.4%	2.01	9.6%	1.34	12.9%	0.99	4.8%	2.64
Total Hospital Net Income (%	6)	12.8%	7.1%	1.80	12.8%	1.00	13.9%	0.92	5.1%	2.53
Return on Equity (%)	-,	0.1%	3.1%	0.05	1.6%	0.09	1.2%	0.12	0.1%	2.61
Current Ratio		0.9	2.9	0.31	1.3	0.66	1.0	0.90	1.5	0.59
Days in Net Patient Accounts	s Receivable	3,099.1	85.9	36.07	276.9	11.19	442.3	7.01	3,788.4	0.82
Average Payment Period		8,959.2	125.5	71.38	717.7	12.48	1183.6	7.57	4,801.8	1.87
Equity Financing (%)		31.3%	57.8%	0.54	40.6%	0.77	33.2%	0.94	37.8%	0.83
Long-Term Debt to Equity Ra	atio	1.3	0.4	3.31	0.9	1.50	1.2	1.12	1.2	1.09
Times Interest Earned		7,406.0	12.0	615.47	29.2	253.55	46.5	159.17	498.3	14.86
Total Asset Turnover		0.0	0.4	0.03	0.1	0.09	0.1	0.13	0.0	1.04
Average Age of Plant (Years	)	1,731.6	19.6	88.50	54.5	31.77	99.6	17.38	1,431.9	1.21
Increase (Decrease) Total N		0.0%	3.9%	0.00	7.7%	0.00	20.1%	0.00	-26.7%	N/A
Outpatient Gross Revenue (		91.1%	67.6%	1.35	88.6%	1.03	85.5%	1.07	88.3%	1.03
Net Revenue Statistics	10 Ho. 1 F F F C C F F F 1									
Inpatient Net Revenue per D	ischarge	\$15,066	\$19,469	0.77	\$17,278	0.87	\$16,973	0.89	\$7,327	2.06
Inpatient Net Revenue per D		\$3,143	\$3,859	0.81	\$3,301	0.95	\$3,576	0.88	\$1,532	2.05
Outpatient Net Revenue per		\$828	\$875	0.95	\$1,111	0.75	\$948	0.87	\$1,004	0.82
Income State		;		ssets	¥ ·, · · ·	1			d Balances	
Gross Patient Revenue (GPR)	\$65,490,195	Cash & Ca	sh Equivalents	33613	-\$12,808,37	1 Curre	nt Liabilities	iilles & i uii		5,370,414
Less Deductions	\$33,617,077		Receivables		\$270,627,02		Term Debt			2,290,701
Net Patient Revenue	\$31,873,118	Other Rece			\$219,577,90	, .	Liabilities			1,289,257
Plus Other Revenue	\$375,430	: Other Mede	A V a D I C 3		ΨΖ 13,311,30		ototal			9,950,372
Total Revenue	\$32,248,548	Land Ruild	lings & Equipme	nt (Net)	\$1,113,004,98		notal		φ1,978	J,300,312
Less Expenses	\$28,123,951	Other Asse		in (INGL)	\$1,713,004,98		stricted Fund Ba	alance	¢ດດ	3,727,111
Non-Operating Gains/Losses	\$20,123,951 \$0	Culci Asse			ψ1,∠33,∠13,93		icted Fund Bala			5,027,856
Net Income	\$4,124,597	Total Asset	c		¢2 882 677 40		Liabilities & Fu			
INELITICOTTE	<b>Φ4,124,39</b> 7	Total Asset	5		\$2,883,677,48	i ; iotai	LIADIIILIES & FUI	nu balance	\$∠,683	3,677,483

# 326 Froedtert Community Hospital - Pewaukee

209 Pewaukee Road Pewaukee, WI 53072

262-956-6150

Fiscal Year: Type:

Control:

07/01 to 06/30

Other Not-For-Profit

GMS General Medical & Surgical County: Analysis Area: Waukesha Southeastern (2A)

Volume Group:

			All GMS Ho	ospitals	Analysis Area 2A		Volume Group 1		FY 2023 vs	s. 2022
Selected Utilization Statistics		FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)										
Adult Medical-Surgical		8.4%	61.5%	0.14	63.8%	0.13	13.7%	0.62	3.8%	2.24
Obstetrics		0.0%	41.1%	N/A	44.7%	N/A	0.0%	N/A	0.0%	N/A
Pediatrics		0.0%	67.0%	N/A	0.0%	N/A	95.3%	N/A	0.0%	N/A
Total Hospital		8.4%	61.6%	0.14	63.4%	0.13	19.0%	0.44	3.8%	2.24
Average Census (Patients)										
Adult Medical-Surgical		0.3	24.9	0.01	22.9	0.01	1.7	0.20	0.3	1.12
Obstetrics		0.0	5.0	N/A	5.1	N/A	0.0	N/A	0.0	N/A
Pediatrics		0.0	1.7	N/A	0.0	N/A	0.3	N/A	0.0	N/A
Total Hospital		0.3	44.9	0.01	42.7	0.01	2.5	0.14	0.3	1.12
Average Length of Stay (Days)										
Adult Medical-Surgical		2.0	4.5	0.44	4.3	0.46	3.5	0.57	1.9	1.03
Obstetrics		0.0	2.4	N/A	2.3	N/A	0.0	N/A	0.0	N/A
Pediatrics		0.0	3.8	N/A	0.0	N/A	3.2	N/A	0.0	N/A
Total Hospital		2.0	4.9	0.41	4.5	0.44	4.4	0.45	1.9	1.03
Surgical Operations										
Inpatient		0	989	N/A	1,038	N/A	63	N/A	0	N/A
Outpatient		0	4,208	N/A	4,019	N/A	1,640	N/A	0	N/A
Inpatient as % of All Surgeries		0.0%	19.0%	N/A	20.5%	N/A	3.7%	N/A	0.0%	N/A
Outpatient Visits										
Non-Emergency Visits		925	131,799	0.01	117,094	0.01	15,186	0.06	57	16.23
Emergency Visits		6,428	16,822	0.38	18,746	0.34	3,910	1.64	5,481	1.17
Full-Time Equivalents (FTEs)						0.44	4.0			
Administrators		2.0	17.5	0.11	14.2	0.14	1.9	1.06	2.0	1.00
Nurses, Licensed		7.6	232.9	0.03	188.0	0.04	31.3	0.24	16.1	0.47
Ancillary Nursing Personnel		0.0	42.6	N/A	37.4	N/A	6.3	N/A	0.0	N/A
All Other Personnel		13.3	453.0	0.03	333.2	0.04	60.7	0.22	18.1	0.73
Total FTEs		22.9	746.0	0.03	572.8	0.04	100.2	0.23	36.2	0.63
FTEs per 100 Patient Census (A	djusted)	04.7	40.0	0.50	40.4	0.40	40.0	0.47	00.0	0.00
Administrators		31.7	12.3	2.58	10.1	3.13	12.8	2.47	36.8	0.86
Nurses, Licensed		120.3	163.8	0.73	134.3	0.90	213.7	0.56	295.2	0.41
Ancillary Nursing Personnel		0.0	30.0	N/A	26.7	N/A	43.1	N/A	0.0	N/A
All Other Personnel		210.6	318.6	0.66	238.0	0.88 0.89	414.9	0.51	332.9	0.63
Total FTEs		362.6	524.6	0.69	409.2		684.6	0.53	664.9	0.55
Total Hospital:		Contract with:			care-certified S			Newborn		•
Beds Set Up & Staffed	4	Health Maintenance	Yes		verage Beds Us	ea	0	Bassii		0
Discharges	62	Organization (HMO)	) .03		ischarges		0	Total I		0
Inpatient Days	123	Preferred Provider		In	patient Days		0	Newb	orn Days	0

Yes

Organization (PPO)

# 326 Froedtert Community Hospital - Pewaukee

Pewaukee, WI 53072

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	4	62	123	8.4%	0.3	2.0
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	3	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	3	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	3	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	2	0	2.0	Surgical Personnel		0	0	0.0
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		2	5	5.0
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		0	0	0.0
Dental Hygienists	0	0	0.0	Occupational Therapists		0	0	0.0
Registered Nurses	4	5	7.6	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		0	0	0.0
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		0	0	0.0
Ancillary Nursing Personnel	0	0	0.0	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		0	6	2.5
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		3	2	3.7
Pharmacy Personnel	0	0	0.0					
Clinical Laboratory Personnel	0	0	0.0		Total	12	20	22.9

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

# 326 Froedtert Community Hospital - Pewaukee

Pewaukee, WI 53072			All GMS Ho	spitals	Analysis Are	a	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	2A Value	Ratio	1 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$9,458,777	38.6%	48.2%	0.80	53.0%	0.73	44.4%	0.87	35.4%	1.09
Medical Assistance	\$3,861,048	15.7%	14.2%	1.11	11.4%	1.39	14.1%	1.11	12.9%	1.22
Commercial	\$10,583,728	43.2%	32.4%	1.33	32.8%	1.31	37.2%	1.16	48.0%	0.90
All Other	\$614,506	2.5%	5.2%	0.48	2.8%	0.90	4.3%	0.59	3.6%	0.69
Deductions as % of Total Gros										
Medicare	\$7,923,153	32.3%	37.1%	0.87	43.5%	0.74	25.2%	1.28	30.3%	1.07
Medical Assistance	\$3,504,399	14.3%	11.2%	1.28	9.4%	1.53	10.0%	1.43	10.6%	1.34
Commercial	\$5,410,257	22.1%	14.9%	1.48	15.9%	1.39	12.1%	1.83	22.0%	1.00
Charity Care	\$85,824	0.4%	0.7%	0.48	0.8%	0.43	0.3%	1.05	0.1%	4.40
Bad Debt	\$479,847	2.0%	0.8%	2.31	0.9%	2.18	0.8%	2.35	3.8%	0.52
All Other	\$297,460	1.2%	3.1%	0.39	1.8%	0.69	3.5%	0.35	0.9%	1.36
Total Deductions	\$17,700,940	72.2%	67.9%	1.06	72.2%	1.00	51.9%	1.39	67.7%	1.07
Other Revenue & Net Gains of	r Losses									
Other Revenue as % of Tota	l Revenue	0.0%	6.4%	N/A	4.3%	N/A	3.9%	N/A	0.0%	N/A
Net Gains/Losses as % of N	et Income	0.0%	11.1%	N/A	N/A	N/A	5.4%	N/A	0.0%	N/A
Expenses as % of Total Exper	ises									
Salary/Fringe Benefits	\$2,923,042	43.0%	41.6%	1.03	38.8%	1.11	47.1%	0.91	40.2%	1.07
Supplies & Services	\$3,200,480	47.1%	52.7%	0.89	53.3%	0.88	43.9%	1.07	49.9%	0.94
Capital Component	\$670,597	9.9%	5.7%	1.72	7.9%	1.25	9.0%	1.10	9.9%	1.00
Fiscal Statistics										
Operating Margin (%)		0.3%	6.4%	0.05	9.2%	0.04	7.7%	0.04	-28.3%	N/A
Total Hospital Net Income (%	6)	0.3%	7.1%	0.05	8.1%	0.04	8.1%	0.04	-28.3%	N/A
Return on Equity (%)	,	0.1%	3.1%	0.04	4.9%	0.03	8.5%	0.02	-8.2%	N/A
Current Ratio		5.7	2.9	1.98	12.4	0.46	2.4	2.36	3.8	1.52
Days in Net Patient Accounts	s Receivable	64.7	85.9	0.75	50.4	1.28	60.0	1.08	104.4	0.62
Average Payment Period		13.2	125.5	0.11	31.3	0.42	45.4	0.29	25.1	0.53
Equity Financing (%)		98.7%	57.8%	1.71	85.9%	1.15	37.9%	2.60	97.7%	1.01
Long-Term Debt to Equity Ra	atio	0.0	0.4	N/A	0.1	N/A	1.0	N/A	0.0	N/A
Times Interest Earned		0.0	12.0	N/A	8.8	N/A	7.3	N/A	0.0	N/A
Total Asset Turnover		0.4	0.4	0.92	0.6	0.64	1.0	0.38	0.3	1.36
Average Age of Plant (Years	)	2.5	19.6	0.13	11.9	0.21	5.6	0.45	1.5	1.67
Increase (Decrease) Total N		20.2%	3.9%	5.11	0.8%	24.15	7.6%	2.67	0.0%	N/A
Outpatient Gross Revenue (		94.5%	67.6%	1.40	68.7%	1.37	83.4%	1.13	92.7%	1.02
Net Revenue Statistics										
Inpatient Net Revenue per D	ischarge	\$11,986	\$19,469	0.62	\$14,690	0.82	\$20,257	0.59	\$18,838	0.64
Inpatient Net Revenue per D		\$5,851	\$3,859	1.52	\$3,206	1.83	\$3,306	1.77	\$7,405	0.79
Outpatient Net Revenue per		\$891	\$875	1.02	\$746	1.19	\$992	0.90	\$871	1.02
Income State	ement	1	Δς	sets	·	:	l iahili	ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$24,518,059	Cash & Ca	sh Equivalents	3013	\$0	Curre	nt Liabilities	lics a rain		\$222,586
Less Deductions	\$17,700,940		Receivables		\$1,207,831		Term Debt			\$0
Net Patient Revenue	\$6,817,119	Other Rece			\$0		Liabilities			\$0
Plus Other Revenue	\$0	Suite reco	DIVUDIOS		ΨΟ		total			\$222,586
Total Revenue	\$6,817,119	Land Build	lings & Equipmer	nt (Net)	\$16,073,686	Cur	COLO			ΨΖΖΖ,000
Less Expenses	\$6,794,119	Other Asse		(1401)	\$59,712	Unres	stricted Fund Ba	lance	¢1 <sup>-</sup>	7,118,643
Non-Operating Gains/Losses	\$0,794,119	: Culci Asse			ΨΟΘ,112		icted Fund Bala		ΨΙ	7,110,0 <del>4</del> 3 \$0
Net Income	\$23,000	Total Asset	c		\$17,341,229		Liabilities & Fun		¢17	ون 7,341,229
INGLINCOME	φ23,000	TOTAL MOSEL	3		φ11,3 <del>4</del> 1,229	iolai	LIADIIIIICS & FUII	u Dalai ice	ФП	1,541,229

108 Southwest Health 1400 Eastside Road Platteville, WI 53818

608-348-2331

Fiscal Year: Type:

07/01 to 06/30 GMS

County: Analysis Area: Volume Group:

Grant Southern (1)

Critical Access Hospital er Not-For-Profit

Control:	Othe
001161011	

		All GMS Ho	spitals	Analysis 1	Area	Volume G	roup	FY 2023 vs	s. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	30.5%	61.5%	0.50	59.9%	0.51	42.9%	0.71	29.4%	1.04
Obstetrics	21.1%	41.1%	0.51	39.5%	0.03	20.5%	1.03	17.3%	1.22
Pediatrics	0.0%	67.0%	N/A	66.9%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	33.6%	61.6%	0.55	61.8%	0.54	39.2%	0.86	32.7%	1.03
Average Census (Patients)									
Adult Medical-Surgical	6.1	24.9	0.25	26.8	0.23	9.2	0.66	5.9	1.04
Obstetrics	1.1	5.0	0.21	4.5	0.23	1.1	0.95	0.9	1.22
Pediatrics	0.0	1.7	N/A	2.8	N/A	0.0	N/A	0.0	N/A
Total Hospital	11.8	44.9	0.26	55.6	0.21	12.6	0.94	11.5	1.03
Average Length of Stay (Days)									
Adult Medical-Surgical	2.0	4.5	0.45	4.5	0.45	3.7	0.54	2.2	0.94
Obstetrics	1.6	2.4	0.65	2.6	0.61	2.0	0.77	1.6	0.98
Pediatrics	0.0	3.8	N/A	4.6	N/A	2.0	N/A	0.0	N/A
Total Hospital	3.6	4.9	0.74	5.1	0.71	3.8	0.96	4.2	0.86
Surgical Operations									
Inpatient	460	989	0.47	948	0.49	224	2.06	441	1.04
Outpatient	1,674	4,208	0.40	4,423	0.38	2,033	0.82	1,509	1.11
Inpatient as % of All Surgeries	21.6%	19.0%	1.13	17.6%	1.22	9.9%	2.18	22.6%	0.95
Outpatient Visits									
Non-Emergency Visits	98,403	131,799	0.75	185,542	0.53	77,115	1.28	90,176	1.09
Emergency Visits	8,195	16,822	0.49	18,373	0.45	11,550	0.71	7,908	1.04
Full-Time Equivalents (FTEs)									
Administrators	38.0	17.5	2.17	18.2	2.08	10.6	3.59	31.0	1.23
Nurses, Licensed	128.0	232.9	0.55	281.6	0.45	97.4	1.31	116.5	1.10
Ancillary Nursing Personnel	11.0	42.6	0.26	39.5	0.28	15.0	0.73	12.1	0.91
All Other Personnel	287.2	453.0	0.63	649.6	0.44	210.0	1.37	271.4	1.06
Total FTEs	464.1	746.0	0.62	989.0	0.47	333.0	1.39	430.9	1.08
FTEs per 100 Patient Census (Adjusted)									
Administrators	59.8	12.3	4.86	11.4	5.24	15.0	3.98	56.2	1.06
Nurses, Licensed	201.4	163.8	1.23	176.3	1.14	138.1	1.46	211.3	0.95
Ancillary Nursing Personnel	17.3	30.0	0.58	24.8	0.70	21.2	0.82	21.9	0.79
All Other Personnel	451.9	318.6	1.42	406.7	1.11	297.9	1.52	492.3	0.92
Total FTEs	730.3	524.6	1.39	619.1	1.18	472.2	1.55	781.7	0.93
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	Nursery:	
Beds Set Up & Staffed 35	Health Maintenance	9		verage Beds Us		1	Bassii	nets	5

Total Hospital:	
Beds Set Up & Staffed	35
Discharges	1,189
Inpatient Days	4,294

Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

Yes

Yes

Average Beds Used Discharges Inpatient Days

Bassinets 30 **Total Births** 243 179 Newborn Days 385

# 108 Southwest Health

Platteville, WI 53818

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	2	20	1,101	2,230	30.5%	6.1	2.0
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	5	0	0	0	0.0%	0.0	0.0
Hospice	5	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	5	0	0	0	0.0%	0.0	0.0
Obstetrics	2	5	245	385	21.1%	1.1	1.6
Psychiatric	1	10	99	1,679	46.0%	4.6	17.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	5	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	38	0	38.0	Surgical Personnel		3	4	3.0
Physicians & Dentists	26	5	29.0	Radiological Services Personnel		11	7	12.6
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		2	2	2.7
Dental Hygienists	0	0	0.0	Occupational Therapists		3	3	3.9
Registered Nurses	75	50	89.5	Occupational Therapy Assistants/Aides		0	1	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		11	3	12.3
Licensed Practical Nurses	17	9	21.4	Physical Therapy Assistants/Aides		2	0	2.0
Ancillary Nursing Personnel	10	11	11.0	Recreational Therapists		1	0	1.0
Physician Assistants	10	4	12.1	Dietitians & Nutritionists		1	1	1.0
Nurse Practitioners	8	6	10.5	Psychologists		1	0	1.0
Certified Registered Nurse Anesthetists	6	3	6.6	Social Workers		2	0	2.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		22	11	26.3
Health Info Mgmt-Administrators/Technicians	9	0	9.0	All Other Personnel		106	45	125.8
Pharmacy Personnel	9	9	13.3					
Clinical Laboratory Personnel	8	5	10.2		Total	399	182	464.1

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

## 108 Southwest Health

108 Southwest Health										
Platteville, WI 53818			All GMS Ho	spitals	Analysis Are	ea	Volume G	roup	FY 2023 vs	3. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	1 Value	Ratio	4 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue		74.5		1 3.13.5		1 3.1.3.5			
Medicare	\$86,268,630	40.7%	48.2%	0.84	43.0%	0.95	47.9%	0.85	41.5%	0.98
Medical Assistance	\$29,781,185	14.1%	14.2%	0.99	12.2%	1.16	13.8%	1.02	14.2%	0.99
Commercial	\$90,159,331	42.6%	32.4%	1.31	35.7%	1.19	33.5%	1.27	42.8%	0.99
All Other	\$5,670,491	2.7%	5.2%	0.51	9.2%	0.29	4.8%	0.56	1.4%	1.85
Deductions as % of Total Gro			<del></del>							
Medicare	\$54,573,242	25.8%	37.1%	0.69	33.3%	0.77	33.7%	0.77	27.4%	0.94
Medical Assistance	\$22,130,960	10.4%	11.2%	0.93	9.7%	1.07	10.5%	0.99	9.3%	1.13
Commercial	\$33,977,786	16.0%	14.9%	1.07	17.9%	0.90	14.1%	1.14	16.0%	1.00
Charity Care	\$232,772	0.1%	0.7%	0.15	0.6%	0.18	0.6%	0.18	0.1%	1.07
Bad Debt	\$2,415,098	1.1%	0.8%	1.34	0.9%	1.24	1.0%	1.10	0.8%	1.45
All Other	\$2,700,298	1.3%	3.1%	0.41	5.1%	0.25	2.9%	0.44	0.1%	8.70
Total Deductions	\$116,030,156	54.8%	67.9%	0.41	67.5%	0.81	62.8%	0.44	53.7%	1.02
Other Revenue & Net Gains of										!.02
Other Revenue as % of Tota		5.1%	6.4%	0.80	3.6%	1.42	6.2%	0.82	5.7%	0.90
Net Gains/Losses as % of N		40.0%	11.1%	3.61	53.3%	0.75	28.7%	1.39	0.776 N/A	N/A
Expenses as % of Total Expe		<del></del>					<del>2</del> 0.1./0	!	!!//	!\\/.\.
Salary/Fringe Benefits	\$55,764,277	60.5%	41.6%	1.45	45.0%	1.34	47.2%	1.28	61.1%	0.99
Supplies & Services	\$30,494,689	33.1%	52.7%	0.63	48.7%	0.68	46.1%	0.72	32.9%	1.01
Capital Component	\$5,980,121	6.5%	5.7%	1.13	6.4%	1.02	6.7%	0.72	6.0%	1.07
Fiscal Statistics	\$5,960,121,	0.5%	J. 1.70	!.!.	0.470	1.02	0.170	0.97	0.070	1.07
		0.70/	6 40/	1 27	2.70/	2.33	6 70/	1 21	14.00/	0.60
Operating Margin (%)	2/ \	8.7%	6.4%	1.37	3.7% 7.7%	2.33 1.79	6.7% 9.1%	1.31	14.0%	0.62
Total Hospital Net Income (	70)	13.7%	7.1%	1.93		2.54		1.51	9.0%	1.52
Return on Equity (%)		9.7%	3.1%	3.16	3.8%		4.6%	2.10	6.1%	1.60
Current Ratio	ta Dagaistable	2.9	2.9	0.99	3.0	0.94	14.3	0.20	3.0	0.96
Days in Net Patient Account	is Receivable	53.7	85.9	0.62	65.9	0.81	49.3	1.09	51.2	1.05
Average Payment Period		63.5	125.5	0.51	98.2	0.65	35.0	1.81	59.2	1.07
Equity Financing (%)		84.6%	57.8%	1.46	50.5%	1.67	57.4%	1.47	85.1%	0.99
Long-Term Debt to Equity R	atio	0.0	0.4	0.12	0.4	0.11	0.1	0.37	0.1	0.94
Times Interest Earned		57.5	12.0	4.78	9.1	6.34	16.7	3.44	25.1	2.29
Total Asset Turnover		0.7	0.4	1.56	0.5	1.40	0.5	1.35	0.7	0.94
Average Age of Plant (Years		10.7	19.6	0.55	15.8	0.67	11.3	0.95	12.8	0.83
Increase (Decrease) Total N		7.7%	3.9%	1.96	7.9%	0.97	3.0%	2.59	18.8%	0.41
Outpatient Gross Revenue (	(% of Total GPR)	82.1%	67.6%	1.22	64.7%	1.27	82.2%	1.00	81.2%	1.01
Net Revenue Statistics									<b>.</b>	
Inpatient Net Revenue per I	•	\$15,558	\$19,469	0.80	\$21,761	0.71	\$12,086	1.29	\$17,142	0.91
Inpatient Net Revenue per [		\$4,337	\$3,859	1.12	\$4,214	1.03	\$3,093	1.40	\$4,460	0.97
Outpatient Net Revenue per	r Visit	\$743	\$875	0.85	\$819	0.91	\$740	1.00	\$744	1.00
Income Stat	ement		As	ssets			Liabili	ities & Fun	d Balances	
Gross Patient Revenue (GPR)	\$211,879,638	Cash & Ca	sh Equivalents		\$26,343,512	Curre	nt Liabilities		\$15	5,252,661
Less Deductions	\$116,030,156	Net Patient	Receivables		\$14,096,665	Eong-	Term Debt		\$6	5,130,480
Net Patient Revenue	\$95,849,482	Other Rece	eivables		\$679,560	Other	Liabilities		\$1	1,980,019
Plus Other Revenue	\$5,194,635	:				Sub	ototal		\$23	3,363,160
Total Revenue	\$101,044,117	Land, Build	lings & Equipmer	nt (Net)	\$46,145,068					
Less Expenses	\$92,239,087	Other Asse	ets	•	\$64,295,600	Unres	stricted Fund Ba	lance	\$128	3,197,247
Non-Operating Gains/Losses	\$5,860,588	:				Restr	icted Fund Bala	nce		\$736,256
Net Income	\$14,665,618	Total Asset	S		\$151,560,405	Total	Liabilities & Fun	d Balance	\$151	1,560,407
	,									

### 305 Froedtert South - Froedtert Pleasant Prairie

9555 76th Street

Pleasant Prairie, WI 53158

262-656-3011

Fiscal Year: Type:

Control:

07/01 to 06/30

GMS

General Medical & Surgical Other Not-For-Profit

County:

Kenosha Southeastern (2A)

Analysis Area:

Volume Group:	6	
Volume Group		FY 2023 vs. 202

		All GMS Ho	ospitals	Analysis 2A	Area	Volume Group 6		FY 2023 vs	. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	73.6%	61.5%	1.20	63.8%	1.15	62.5%	1.18	40.9%	1.80
Obstetrics	75.7%	41.1%	1.84	44.7%	0.07	35.5%	2.13	14.4%	5.27
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	90.3%	N/A	0.0%	N/A
Total Hospital	74.3%	61.6%	1.21	63.4%	1.17	61.3%	1.21	38.0%	1.95
Average Census (Patients)									
Adult Medical-Surgical	58.8	24.9	2.36	22.9	2.57	27.9	2.11	68.4	0.86
Obstetrics	3.0	5.0	0.60	5.1	0.60	4.2	0.72	3.9	0.78
Pediatrics	0.0	1.7	N/A	0.0	N/A	3.6	N/A	0.0	N/A
Total Hospital	71.3	44.9	1.59	42.7	1.67	54.3	1.31	85.6	0.83
Average Length of Stay (Days)									
Adult Medical-Surgical	5.1	4.5	1.12	4.3	1.18	4.4	1.15	5.4	0.95
Obstetrics	1.9	2.4	0.78	2.3	0.81	2.4	0.78	2.1	0.89
Pediatrics	0.0	3.8	N/A	0.0	N/A	3.4	N/A	0.0	N/A
Total Hospital	5.1	4.9	1.05	4.5	1.14	4.7	1.09	5.4	0.95
Surgical Operations									
Inpatient	1,277	989	1.29	1,038	1.23	1,120	1.14	1,354	0.94
Outpatient	5,247	4,208	1.25	4,019	1.31	5,321	0.99	5,296	0.99
Inpatient as % of All Surgeries	19.6%	19.0%	1.03	20.5%	0.95	17.4%	1.13	20.4%	0.96
Outpatient Visits									
Non-Emergency Visits	462,108	131,799	3.51	117,094	3.95	201,183	2.30	468,153	0.99
Emergency Visits	39,510	16,822	2.35	18,746	2.11	23,507	1.68	46,486	0.85
Full-Time Equivalents (FTEs)									
Administrators	59.3	17.5	3.39	14.2	4.18	18.1	3.27	58.5	1.01
Nurses, Licensed	500.2	232.9	2.15	188.0	2.66	312.2	1.60	529.0	0.95
Ancillary Nursing Personnel	55.4	42.6	1.30	37.4	1.48	44.9	1.23	55.2	1.00
All Other Personnel	1,051.7	453.0	2.32	333.2	3.16	592.5	1.78	1,079.4	0.97
Total FTEs	1,666.5	746.0	2.23	572.8	2.91	967.7	1.72	1,722.0	0.97
FTEs per 100 Patient Census (Adjusted)									
Administrators	21.7	12.3	1.77	10.1	2.15	9.7	2.23	20.2	1.08
Nurses, Licensed	183.6	163.8	1.12	134.3	1.37	167.7	1.09	182.9	1.00
Ancillary Nursing Personnel	20.3	30.0	0.68	26.7	0.76	24.1	0.84	19.1	1.06
All Other Personnel	386.0	318.6	1.21	238.0	1.62	318.3	1.21	373.3	1.03
Total FTEs	611.6	524.6	1.17	409.2	1.49	519.9	1.18	595.5	1.03
Total Hospital:	Contract with:		Medi	care-certified S	care-certified Swing Beds:		Newborn	n Nursery:	

Beds Set Up & Staffed	96
Discharges	5,099
Inpatient Days	26,035

Contract with: Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

No No Medicare-certified Swing Beds: Average Beds Used Discharges Inpatient Days

Newborn Nursery: 0 Bassinets 4 0 553 **Total Births** 0 Newborn Days 1,089

# 305 Froedtert South - Froedtert Pleasant Prairie

Pleasant Prairie, WI 53158

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	80	4,206	21,478	73.6%	58.8	5.1
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	4	0	0	0	0.0%	0.0	0.0
Hospice	4	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	4	587	1,105	75.7%	3.0	1.9
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	12	348	3,452	78.8%	9.5	9.9
Step-Down (Special Care)	1	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	2	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Num	ıber	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-1	Гime	Part-Time	FTE
Administrators/Assistant Administrators	57	5	59.3	Surgical Personnel	2	5	7	30.5
Physicians & Dentists	52	11	56.8	Radiological Services Personnel	30	6	46	64.2
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	1:	2	10	19.5
Dental Hygienists	0	0	0.0	Occupational Therapists		6	8	10.0
Registered Nurses	299	276	474.3	Occupational Therapy Assistants/Aides		1	1	1.1
Certified Nurse Midwives	0	0	0.0	Physical Therapists	2	5	8	30.6
Licensed Practical Nurses	5	5	7.3	Physical Therapy Assistants/Aides	10	0	12	16.4
Ancillary Nursing Personnel	28	50	55.4	Recreational Therapists	(	0	0	0.0
Physician Assistants	9	3	10.1	Dietitians & Nutritionists		4	1	4.5
Nurse Practitioners	15	6	18.6	Psychologists	(	0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers	(	6	3	8.6
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals	110	6	79	161.0
Health Info Mgmt-Administrators/Technicians	45	2	46.4	All Other Personnel	410	6	154	496.0
Pharmacy Personnel	37	19	45.1					
Clinical Laboratory Personnel	42	17	51.2		Total 1,24	6	723	1,666.5

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

### 305 Froedtert South - Froedtert Pleasant Prairie

Pleasant Prairie, WI 53158	. r iododiit i raino		All GMS Hos	spitals	Analysis Are	а	Volume Gr	oup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	2A Value	Ratio	6 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$571,389,399	48.2%	48.2%	1.00	53.0%	0.91	44.9%	1.07	48.6%	0.99
Medical Assistance	\$184,919,143	15.6%	14.2%	1.10	11.4%	1.37	18.0%	0.87	16.6%	0.94
Commercial	\$406,070,989	34.2%	32.4%	1.06	32.8%	1.04	32.5%	1.05	32.8%	1.04
All Other	\$23,652,228	2.0%	5.2%	0.38	2.8%	0.71	4.6%	0.44	2.0%	0.99
Deductions as % of Total Gro										
Medicare	\$474,591,500	40.0%	37.1%	1.08	43.5%	0.92	35.8%	1.12	39.5%	1.01
Medical Assistance	\$166,613,451	14.0%	11.2%	1.26	9.4%	1.50	14.0%	1.00	14.7%	0.96
Commercial	\$145,206,997	12.2%	14.9%	0.82	15.9%	0.77	13.9%	0.88	11.7%	1.04
Charity Care	\$12,651,936	1.1%	0.7%	1.46	0.8%	1.30	0.5%	2.00	1.1%	0.98
Bad Debt	\$8,327,823	0.7%	0.8%	0.83	0.9%	0.78	0.8%	0.85	0.6%	1.23
All Other	\$13,871,313	1.2%	3.1%	0.37	1.8%	0.67	2.9%	0.41	1.2%	0.99
Total Deductions	\$821,263,020	69.2%	67.9%	1.02	72.2%	0.96	67.9%	1.02	68.8%	1.01
Other Revenue & Net Gains o					!			!:: <del></del>	9.0.9.70	!!
Other Revenue as % of Total		2.0%	6.4%	0.31	4.3%	0.46	6.1%	0.33	1.6%	1.26
Net Gains/Losses as % of N		53.4%	11.1%	4.83	N/A	N/A	10.0%	5.35	332.5%	0.16
Expenses as % of Total Expenses						! ?//				
Salary/Fringe Benefits	\$187,480,104	52.4%	41.6%	1.26	38.8%	1.35	43.9%	1.19	52.3%	1.00
Supplies & Services	\$141,010,928	39.4%	52.7%	0.75	53.3%	0.74	49.1%	0.80	39.5%	1.00
Capital Component	\$28,996,943;	8.1%	5.7%	1.41	7.9%	1.02	6.9%	1.17	8.2%	0.99
Fiscal Statistics	Ψ20,990,9431			!:7!	1.370			!:!!		0.33
Operating Margin (%)		4.0%	6.4%	0.62	9.2%	0.43	7.1%	0.56	4.7%	0.85
Total Hospital Net Income (9	<b>6</b> )	8.1%	7.1%	1.14	8.1%	1.00	7.1%	1.04	-2.1%	N/A
Return on Equity (%)	·0)	5.2%	3.1%	1.69	4.9%	1.06	2.1%	2.47	-1.3%	N/A
Current Ratio		5.7	2.9	1.09	12.4	0.46	2.176	2.47	-1.5 <i>7</i> 6 5.4	1.05
Days in Net Patient Account	s Possivable	54.7	85.9	0.64	50.4	1.08	119.9	0.46	52.2	1.05
Average Payment Period	s Neceivable	38.3	125.5	0.04	31.3	1.22	229.7	0.40	36.7	1.03
Equity Financing (%)		89.8%	57.8%	1.55	85.9%	1.05	53.3%	1.68	89.9%	1.04
Long-Term Debt to Equity R	otio	0.0	0.4	1.55 N/A	0.1	N/A	0.5	1.00 N/A	0.0	N/A
Times Interest Earned	allo				8.8	N/A	9.1			
Total Asset Turnover		0.0 0.6	12.0 0.4	N/A			0.3	N/A	0.0 0.6	N/A
				1.43	0.6	1.00		2.29		0.94
Average Age of Plant (Years		13.4	19.6	0.69	11.9	1.13	25.3	0.53	13.1	1.03
Increase (Decrease) Total N		-0.3%	3.9%	N/A	0.8%	N/A	4.1%	N/A	5.6%	N/A
Outpatient Gross Revenue (	% of Total GPR)	73.7%	67.6%	1.09	68.7%	1.07	71.5%	1.03	70.1%	1.05
Net Revenue Statistics	· · ·	040.040	040.400	0.00	<b>#44.000</b>	4.04	<b>#40.000</b>	4.05	<b>040.440</b>	0.00
Inpatient Net Revenue per D		\$19,249	\$19,469	0.99	\$14,690	1.31	\$18,306	1.05	\$19,418	0.99
Inpatient Net Revenue per D		\$3,753	\$3,859	0.97	\$3,206	1.17	\$3,976	0.94	\$3,570	1.05
Outpatient Net Revenue per	Visit	\$548	\$875	0.63	\$746	0.73	\$752	0.73	\$505	1.08
Income State		1		sets		1		ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$1,186,031,760		sh Equivalents		\$42,271,137	Curre	ent Liabilities		\$34	1,630,672
Less Deductions	\$821,263,020		t Receivables		\$54,626,394	, .	-Term Debt			\$0
Net Patient Revenue	\$364,768,740	Other Rece	eivables		\$437,561		Liabilities			7,585,385
Plus Other Revenue	\$7,443,387	1				Sub	ototal		\$62	2,216,057
Total Revenue	\$372,212,126		lings & Equipmer	nt (Net)	\$230,483,972	1				
Less Expenses	\$357,487,975	Other Asse	ets		\$282,412,001		stricted Fund Ba			3,015,008
Non-Operating Gains/Losses	\$16,893,659					Restr	icted Fund Balaı	nce	\$2	2,668,070
Net Income	\$31,617,810	Total Asset	S		\$610,231,065	Total	Liabilities & Fun	d Balance	\$610	0,231,065

# 111 Aspirus Divine Savior Hospital & Clinics

2817 New Pinery Road Portage, WI 53901 608-742-4131

Fiscal Year: 07/01 to 06/30

Type: GMS

Control:

General Medical & Surgical

Other Not-For-Profit

County: Analysis Area:

Columbia Southern (1)

Volume Group:

		All GMS Hospitals		Analysis	Area	Volume Group 4		FY 2023 vs	s. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)	1 1 2020	Value	ratio	Value	ratio	Value	ratio	1 1 2022	rtatio
Adult Medical-Surgical	22.1%	61.5%	0.36	59.9%	0.37	42.9%	0.52	27.7%	0.80
Obstetrics	6.2%	41.1%	0.35	39.5%	0.01	20.5%	0.30	8.5%	0.73
Pediatrics	0.0%	67.0%	0.15 N/A	66.9%	N/A	0.0%	0.50 N/A	0.0%	N/A
Total Hospital	19.5%	61.6%	0.32	61.8%	0.32	39.2%	0.50	25.6%	0.76
Average Census (Patients)		01.070	0.02			39.270	0.50	29.070	0.70
Adult Medical-Surgical	8.9	24.9	0.36	26.8	0.33	9.2	0.96	11.1	0.80
Obstetrics	0.6	5.0	0.11	4.5	0.12	1.1	0.50	0.8	0.73
Pediatrics	0.0	1.7	N/A	2.8	N/A	0.0	N/A	0.0	N/A
Total Hospital	10.7	44.9	0.24	55.6	0.19	12.6	0.85	14.1	0.76
Average Length of Stay (Days)									
Adult Medical-Surgical	3.7	4.5	0.82	4.5	0.83	3.7	1.00	4.1	0.91
Obstetrics	1.8	2.4	0.76	2.6	0.71	2.0	0.91	1.7	1.06
Pediatrics	0.0	3.8	N/A	4.6	N/A	2.0	N/A	0.0	N/A
Total Hospital	3.6	4.9	0.75	5.1	0.72	3.8	0.96	4.0	0.91
Surgical Operations									
Inpatient	191	989	0.19	948	0.20	224	0.85	258	0.74
Outpatient	2,743	4,208	0.65	4,423	0.62	2,033	1.35	2,726	1.01
Inpatient as % of All Surgeries	6.5%	19.0%	0.34	17.6%	0.37	9.9%	0.66	8.6%	0.75
Outpatient Visits									
Non-Emergency Visits	68,103	131,799	0.52	185,542	0.37	77,115	0.88	66,915	1.02
Emergency Visits	15,435	16,822	0.92	18,373	0.84	11,550	1.34	15,038	1.03
Full-Time Equivalents (FTEs)									
Administrators	12.0	17.5	0.69	18.2	0.66	10.6	1.13	18.0	0.67
Nurses, Licensed	55.8	232.9	0.24	281.6	0.20	97.4	0.57	101.5	0.55
Ancillary Nursing Personnel	12.3	42.6	0.29	39.5	0.31	15.0	0.82	16.8	0.74
All Other Personnel	139.0	453.0	0.31	649.6	0.21	210.0	0.66	191.1	0.73
Total FTEs	219.2	746.0	0.29	989.0	0.22	333.0	0.66	327.3	0.67
FTEs per 100 Patient Census (Adjusted)						[			
Administrators	16.8	12.3	1.37	11.4	1.47	15.0	1.12	21.4	0.79
Nurses, Licensed	78.3	163.8	0.48	176.3	0.44	138.1	0.57	120.7	0.65
Ancillary Nursing Personnel	17.3	30.0	0.58	24.8	0.70	21.2	0.82	19.9	0.87
All Other Personnel	194.9	318.6	0.61	406.7	0.48	297.9	0.65	227.2	0.86
Total FTEs	307.4	524.6	0.59	619.1	0.50	472.2	0.65	389.2	0.79
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	Nursery:	

Total Hospital: Beds Set Up & Staffed 55 Discharges 1,074 Inpatient Days 3,911 Contract with: Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

Yes Yes Medicare-certified Swing Beds: Average Beds Used Discharges Inpatient Days

Newborn Nursery: 0 Bassinets 109 1 **Total Births** 54 Newborn Days

9

161

# 111 Aspirus Divine Savior Hospital & Clinics

Portage, WI 53901

-		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	2	40	864	3,233	22.1%	8.9	3.7
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	3	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	4	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	9	111	204	6.2%	0.6	1.8
Psychiatric	4	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	4	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	1	6	100	474	21.6%	1.3	4.7
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	1	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	12	0	12.0	Surgical Personnel		5	2	6.0
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		6	2	6.9
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		5	1	5.1
Dental Hygienists	0	0	0.0	Occupational Therapists		2	2	3.8
Registered Nurses	44	15	54.0	Occupational Therapy Assistants/Aides		1	1	1.7
Certified Nurse Midwives	0	0	0.0	Physical Therapists		13	4	14.8
Licensed Practical Nurses	0	2	1.8	Physical Therapy Assistants/Aides		1	3	2.8
Ancillary Nursing Personnel	11	4	12.3	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		1	1	2.3
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		23	12	31.8
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		40	14	45.6
Pharmacy Personnel	4	2	6.2					
Clinical Laboratory Personnel	7	0	7.0		Total	178	68	219.2

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

## 111 Aspirus Divine Savior Hospital & Clinics

Portage, WI 53901			All GMS Hos	spitals	Analysis Are	а	Volume Gr	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	1 Value	Ratio	4 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$92,756,406	44.8%	48.2%	0.93	43.0%	1.04	47.9%	0.94	43.0%	1.04
Medical Assistance	\$33,391,140	16.1%	14.2%	1.13	12.2%	1.33	13.8%	1.16	15.8%	1.02
Commercial	\$70,336,462	33.9%	32.4%	1.05	35.7%	0.95	33.5%	1.01	36.0%	0.94
All Other	\$10,781,189	5.2%	5.2%	0.99	9.2%	0.57	4.8%	1.09	5.2%	1.01
Deductions as % of Total Gros	ss Patient Revenue									
Medicare	\$69,976,091	33.8%	37.1%	0.91	33.3%	1.02	33.7%	1.00	31.8%	1.06
Medical Assistance	\$27,509,073	13.3%	11.2%	1.19	9.7%	1.37	10.5%	1.26	12.5%	1.06
Commercial	\$27,494,993	13.3%	14.9%	0.89	17.9%	0.74	14.1%	0.94	14.2%	0.94
Charity Care	\$1,231,954	0.6%	0.7%	0.81	0.6%	0.96	0.6%	0.97	0.8%	0.76
Bad Debt	\$2,493,268	1.2%	0.8%	1.42	0.9%	1.31	1.0%	1.16	0.6%	2.08
All Other	\$6,805,620	3.3%	3.1%	1.05	5.1%	0.65	2.9%	1.12	3.0%	1.10
Total Deductions	\$135,510,999	65.4%	67.9%	0.96	67.5%	0.97	62.8%	1.04	62.8%	1.04
Other Revenue & Net Gains of										
Other Revenue as % of Tota		2.8%	6.4%	0.44	3.6%	0.77	6.2%	0.45	4.6%	0.61
Net Gains/Losses as % of N		N/A	11.1%	N/A	53.3%	N/A	28.7%	N/A	91.9%	N/A
Expenses as % of Total Exper										
Salary/Fringe Benefits	\$34,356,215	41.6%	41.6%	1.00	45.0%	0.93	47.2%	0.88	49.0%	0.85
Supplies & Services	\$42,324,547	51.3%	52.7%	0.97	48.7%	1.05	46.1%	1.11	44.4%	1.15
Capital Component	\$5,888,066	7.1%	5.7%	1.24	6.4%	1.12	6.7%	1.07	6.6%	1.08
Fiscal Statistics										
Operating Margin (%)		-11.8%	6.4%	N/A	3.7%	N/A	6.7%	N/A	-0.5%	22.99
Total Hospital Net Income (%	6)	-11.2%	7.1%	N/A	7.7%	N/A	9.1%	N/A	-6.8%	1.66
Return on Equity (%)	~,	-9.6%	3.1%	N/A	3.8%	N/A	4.6%	N/A	-3.9%	2.47
Current Ratio		3.1	2.9	1.06	3.0	1.01	14.3	0.21	1.8	1.73
Days in Net Patient Accounts	s Receivable	53.8	85.9	0.63	65.9	0.82	49.3	1.09	61.3	0.88
Average Payment Period	7.1000174210	29.6	125.5	0.24	98.2	0.30	35.0	0.85	68.3	0.43
Equity Financing (%)		57.8%	57.8%	1.00	50.5%	1.14	57.4%	1.01	65.2%	0.89
Long-Term Debt to Equity Ra	atio	0.6	0.4	1.53	0.4	1.42	0.1	4.67	0.4	1.66
Times Interest Earned	3110	-16.4	12.0	N/A	9.1	N/A	16.7	N/A	-9.3	1.76
Total Asset Turnover		0.9	0.4	2.00	0.5	1.79	0.5	1.73	0.6	1.39
Average Age of Plant (Years	\	15.0	19.6	0.77	15.8	0.95	11.3	1.33	14.7	1.02
Increase (Decrease) Total N		-11.4%	3.9%	N/A	7.9%	N/A	3.0%	N/A	1.8%	N/A
Outpatient Gross Revenue (		85.0%	67.6%	1.26	64.7%	1.31	82.2%	1.03	83.2%	1.02
Net Revenue Statistics	70 OF TOTAL GERY)	09.070	07.0%	1.40	04.7 /0		04.470	1.05	03.270	1.02
Inpatient Net Revenue per D	ischarge	\$8,488	\$19,469	0.44	\$21.761	0.39	\$12,086	0.70	\$8,728	0.97
Inpatient Net Revenue per D		\$2,301	\$3,859	0.60	\$4,214	0.55	\$3,093	0.74	\$2,188	1.05
Outpatient Net Revenue per		\$780	\$875	0.89	\$819	0.95	\$740	1.05	\$2,100 \$866	0.90
		\$100	1	-	φοισ	:	•			0.90
Income State		0		sets	<b>#4 004 070</b>			ties & Fun	d Balances	070 400
Gross Patient Revenue (GPR)	\$207,265,198		sh Equivalents		\$1,361,679		ent Liabilities			5,272,193
Less Deductions	\$135,510,999		Receivables		\$10,578,985		-Term Debt			9,871,507
Net Patient Revenue	\$71,754,199	Other Rece	eivables		\$77,709		Liabilities			\$364,980
Plus Other Revenue	\$2,067,528			-4 (NI -4)	<b>#</b> 00 440 500	Sub	ototal		\$36	6,508,680
Total Revenue	\$73,821,724	The state of the s	lings & Equipmer	ıt (Net)	\$66,446,568	1				
Less Expenses	\$82,568,828	Other Asse	ets		\$8,041,999		stricted Fund Ba		\$49	9,998,259
Non-Operating Gains/Losses	\$404,298				400 700 0 :-		icted Fund Balaı			\$84,632
Net Income	-\$8,342,806	Total Asset	S		\$86,506,940	otal	Liabilities & Fun	d Balance	\$86	5,506,939

112 Crossing Rivers Health

37868 US Highway 18 Prairie du Chien, WI 53821

608-357-2000

Discharges

Inpatient Days

484

1,916

Fiscal Year: Type:

Control:

01/01 to 12/31

GMS Critical Access Hospital

Other Not-For-Profit

County: Analysis Area:

73

606

**Total Births** 

Newborn Days

135

242

Crawford Southwestern (5B)

Volume Group:

		All GMS Ho	ospitals	Analysis	Area	Volume G	Group	FY 2023 v	/s. 2022
		SINIS I I		5B		3	F	2020	<b></b>
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	18.5%	61.5%	0.30	47.2%	0.39	32.8%	0.57	17.4%	1.07
Obstetrics	20.3%	41.1%	0.49	53.6%	0.02	18.9%	1.07	23.3%	0.87
Pediatrics	0.0%	67.0%	N/A	32.3%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	21.0%	61.6%	0.34	51.9%	0.40	35.7%	0.59	18.6%	1.13
Average Census (Patients)									
Adult Medical-Surgical	3.9	24.9	0.16	17.2	0.23	5.6	0.70	3.6	1.07
Obstetrics	0.8	5.0	0.16	4.4	0.19	0.8	0.99	0.9	0.87
Pediatrics	0.0	1.7	N/A	0.6	N/A	0.0	N/A	0.0	N/A
Total Hospital	5.2	44.9	0.12	28.6	0.18	8.1	0.65	4.6	1.13
Average Length of Stay (Days)									
Adult Medical-Surgical	3.8	4.5	0.84	3.7	1.04	3.8	1.00	2.8	1.34
Obstetrics	2.1	2.4	0.86	2.0	1.04	2.1	1.00	2.4	0.88
Pediatrics	0.0	3.8	N/A	2.4	N/A	0.0	N/A	0.0	N/A
Total Hospital	4.0	4.9	0.82	4.2	0.94	3.8	1.04	2.2	1.77
Surgical Operations									
Inpatient	87	989	0.09	840	0.10	135	0.65	93	0.94
Outpatient	936	4,208	0.22	3,492	0.27	1,616	0.58	746	1.25
Inpatient as % of All Surgeries	8.5%	19.0%	0.45	19.4%	0.44	7.7%	1.11	11.1%	0.77
Outpatient Visits									
Non-Emergency Visits	6,426	131,799	0.05	137,645	0.05	55,406	0.12	5,859	1.10
Emergency Visits	5,908	16,822	0.35	15,585	0.38	8,784	0.67	4,906	1.20
Full-Time Equivalents (FTEs)									
Administrators	24.0	17.5	1.37	13.0	1.85	10.8	2.22	23.0	1.04
Nurses, Licensed	84.1	232.9	0.36	152.9	0.55	65.3	1.29	79.8	1.05
Ancillary Nursing Personnel	9.2	42.6	0.22	23.1	0.40	8.4	1.09	7.7	1.20
All Other Personnel	188.8	453.0	0.42	424.9	0.44	151.7	1.24	174.1	1.08
Total FTEs	306.2	746.0	0.41	613.9	0.50	236.3	1.30	284.5	1.08
FTEs per 100 Patient Census (Adjusted)									
Administrators	58.3	12.3	4.75	7.6	7.69	21.5	2.71	61.1	0.96
Nurses, Licensed	204.5	163.8	1.25	89.3	2.29	129.7	1.58	211.8	0.97
Ancillary Nursing Personnel	22.4	30.0	0.75	13.5	1.66	16.8	1.34	20.5	1.10
All Other Personnel	459.0	318.6	1.44	248.3	1.85	301.4	1.52	462.1	0.99
Total FTEs	744.3	524.6	1.42	358.8	2.07	469.3	1.59	755.4	0.99
Total Hospital:	Contract with:	Medicare-certified Swing Beds:				Newborn	Nursery:		
Beds Set Up & Staffed 25	Health Maintenance		A	verage Beds Us	sed	0	Bassi	nets	4
D: 1		. Yes	_			70		D: 41	405

Yes

Yes

Organization (HMO)

Organization (PPO)

Preferred Provider

Discharges

Inpatient Days

# **112 Crossing Rivers Health** Prairie du Chien, WI 53821

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	2	21	373	1,421	18.5%	3.9	3.8
Orthopedic	5	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	5	0	0	0	0.0%	0.0	0.0
Hospice	2	0	39	199	0.0%	0.5	5.1
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	5	0	0	0	0.0%	0.0	0.0
Obstetrics	1	4	142	296	20.3%	0.8	2.1
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	5	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	24	0	24.0	Surgical Personnel		4	0	4.0
Physicians & Dentists	5	2	6.4	Radiological Services Personnel		9	2	10.7
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		7	3	8.2
Dental Hygienists	0	0	0.0	Occupational Therapists		2	1	2.8
Registered Nurses	62	11	66.7	Occupational Therapy Assistants/Aides		1	0	1.0
Certified Nurse Midwives	2	0	2.0	Physical Therapists		3	1	3.4
Licensed Practical Nurses	4	0	4.0	Physical Therapy Assistants/Aides		5	0	5.0
Ancillary Nursing Personnel	8	4	9.2	Recreational Therapists		0	0	0.0
Physician Assistants	1	2	1.8	Dietitians & Nutritionists		1	0	1.0
Nurse Practitioners	8	2	8.4	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	3	0	3.0	Social Workers		2	3	4.4
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		27	8	30.5
Health Info Mgmt-Administrators/Technicians	1	0	1.0	All Other Personnel		76	13	84.8
Pharmacy Personnel	3	2	4.3					
Clinical Laboratory Personnel	8	2	8.8		Total	276	57	306.2

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

## 112 Crossing Rivers Health

Prairie du Chien, WI 53821			All GMS Hos	spitals	Analysis Are	a	Volume Gr	oup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	5B Value	Ratio	3 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total 0	Gross Patient Revenue									
Medicare	\$55,266,406	46.3%	48.2%	0.96	47.0%	0.99	50.4%	0.92	48.0%	0.96
Medical Assistance	\$16,975,174	14.2%	14.2%	1.00	10.2%	1.39	11.9%	1.19	14.9%	0.96
Commercial	\$45,178,659	37.8%	32.4%	1.17	34.4%	1.10	34.9%	1.08	35.3%	1.07
All Other	\$1,993,359	1.7%	5.2%	0.32	8.4%	0.20	2.7%	0.61	1.8%	0.90
Deductions as % of Total Gros										
Medicare	\$30,207,438	25.3%	37.1%	0.68	34.0%	0.74	34.8%	0.73	14.2%	1.79
Medical Assistance	\$11,523,905	9.7%	11.2%	0.86	8.1%	1.19	8.4%	1.15	7.0%	1.38
Commercial	\$10,977,863	9.2%	14.9%	0.62	15.7%	0.59	13.4%	0.69	4.8%	1.90
Charity Care	\$597,564	0.5%	0.7%	0.69	1.1%	0.46	0.7%	0.72	0.9%	0.56
Bad Debt	-\$829,070	-0.7%	0.8%	N/A	0.9%	N/A	1.0%	N/A	0.6%	N/A
All Other	\$137,547	0.1%	3.1%	0.04	6.3%	0.02	1.9%	0.06	14.3%	0.01
Total Deductions	\$52,615,247	44.1%	67.9%	0.65	66.1%	0.67	60.1%	0.73	41.8%	1.05
Other Revenue & Net Gains or										!
Other Revenue as % of Total		1.1%	6.4%	0.18	22.5%	0.05	3.7%	0.31	1.0%	1.13
Net Gains/Losses as % of Net		74.6%	11.1%	6.74	110.0%	0.68	21.8%	3.43	N/A	N/A
Expenses as % of Total Expen		17.070								!\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\
Salary/Fringe Benefits	\$39,633,358	59.9%	41.6%	1.44	54.1%	1.11	46.1%	1.30	62.0%	0.97
Supplies & Services	\$21,946,122	33.2%	52.7%	0.63	41.9%	0.79	46.6%	0.71	29.8%	1.11
Capital Component	\$4,611,562;	7.0%	5.7%	1.21	4.0%	1.75	7.3%	0.96	8.3%	0.84
Fiscal Statistics	Ψ4,011,3021				4.070	!./.٧		0.90		0.04
Operating Margin (%)		2.0%	6.4%	0.32	-0.2%	N/A	8.5%	0.24	7.0%	0.29
Total Hospital Net Income (%		7.5%	7.1%	1.06	2.0%	3.77	10.7%	0.24	1.9%	3.99
·	3)	4.9%	3.1%	1.61	1.6%	3.05	2.9%	1.71	1.0%	4.74
Return on Equity (%) Current Ratio		6.3	2.9	2.21	31.1	0.20	1.7	3.69	4.3	1.46
	Pagaiyahla	53.7	85.9	0.63	60.3	0.20	136.5	0.39	4.3 77.6	0.69
Days in Net Patient Accounts	Receivable	27.4			10.3	2.66			47.7	
Average Payment Period		70.8%	125.5	0.22	87.7%	0.81	286.0	0.10		0.57
Equity Financing (%)	4:_		57.8%	1.23			49.5%	1.43	68.3%	1.04
Long-Term Debt to Equity Ra	шо	0.4	0.4	0.90	0.1	6.30	0.6	0.56	0.4	0.95
Times Interest Earned		8.0	12.0	0.67	12.7	0.63	15.7	0.51	2.2	3.61
Total Asset Turnover		0.6	0.4	1.44	0.8	0.78	0.3	2.34	0.6	1.06
Average Age of Plant (Years		10.6	19.6	0.54	10.0	1.06	26.1	0.41	9.4	1.12
Increase (Decrease) Total No		8.8%	3.9%	2.22	-2.2%	N/A	9.7%	0.90	6.9%	1.27
Outpatient Gross Revenue (	% of lotal GPR)	89.4%	67.6%	1.32	82.8%	1.08	84.3%	1.06	82.5%	1.08
Net Revenue Statistics		<b>040.740</b>	040.400	4.04	<b>#40.000</b>	4.00	<b>#44.000</b>	4.00	<b>4.7.400</b>	4.45
Inpatient Net Revenue per D		\$19,718	\$19,469	1.01	\$19,060	1.03	\$14,823	1.33	\$17,102	1.15
Inpatient Net Revenue per D		\$5,108	\$3,859	1.32	\$4,078	1.25	\$3,524	1.45	\$4,460	1.15
Outpatient Net Revenue per	Visit	\$4,455	\$875	5.09	\$880	5.06	\$832	5.35	\$4,442	1.00
Income State				sets		:		ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$119,413,597		sh Equivalents		\$16,029,856		nt Liabilities			1,684,793
Less Deductions	\$52,615,247		t Receivables		\$9,830,582		Term Debt		\$27	7,245,803
Net Patient Revenue	\$66,798,350	Other Rece	eivables		\$403,577		Liabilities			\$0
Plus Other Revenue	\$764,386	1				Sub	ototal		\$31	,930,596
Total Revenue	\$67,562,737		lings & Equipmer	nt (Net)	\$41,344,382	:				
Less Expenses	\$66,191,042	Other Asse	ets		\$41,824,308		stricted Fund Ba		\$77	7,502,109
Non-Operating Gains/Losses	\$4,029,194	:					icted Fund Balaı			\$449,367
Net Income	\$5,400,889	Total Asset	S		\$109,432,705	Total	Liabilities & Fun	d Balance	\$109	,432,705

#### 113 Sauk Prairie Healthcare

260 26th Street

Prairie du Sac, WI 53578

608-643-3311

Fiscal Year: Type:

Control:

01/01 to 12/31

Other Not-For-Profit

GMS

General Medical & Surgical

County: Analysis Area: Sauk Southern (1)

Volume Group: 6

		All GMS Ho	spitals	Analysis	Area	Volume G	roup	FY 2023 vs.	2022
				1		6			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	21.2%	61.5%	0.34	59.9%	0.35	62.5%	0.34	37.1%	0.57
Obstetrics	81.3%	41.1%	1.98	39.5%	0.06	35.5%	2.29	67.4%	1.21
Pediatrics	0.0%	67.0%	N/A	66.9%	N/A	90.3%	N/A	0.0%	N/A
Total Hospital	25.0%	61.6%	0.41	61.8%	0.41	61.3%	0.41	37.4%	0.67
Average Census (Patients)									
Adult Medical-Surgical	6.4	24.9	0.25	26.8	0.24	27.9	0.23	11.1	0.57
Obstetrics	2.4	5.0	0.49	4.5	0.54	4.2	0.58	2.0	1.21
Pediatrics	0.0	1.7	N/A	2.8	N/A	3.6	N/A	0.0	N/A
Total Hospital	9.0	44.9	0.20	55.6	0.16	54.3	0.17	13.5	0.67
Average Length of Stay (Days)									
Adult Medical-Surgical	3.0	4.5	0.66	4.5	0.67	4.4	0.68	3.1	0.97
Obstetrics	2.1	2.4	0.87	2.6	0.82	2.4	0.88	1.9	1.10
Pediatrics	0.0	3.8	N/A	4.6	N/A	3.4	N/A	0.0	N/A
Total Hospital	2.0	4.9	0.41	5.1	0.39	4.7	0.42	2.5	0.80
Surgical Operations									
Inpatient	345	989	0.35	948	0.36	1,120	0.31	669	0.52
Outpatient	4,517	4,208	1.07	4,423	1.02	5,321	0.85	3,927	1.15
Inpatient as % of All Surgeries	7.1%	19.0%	0.37	17.6%	0.40	17.4%	0.41	14.6%	0.49
Outpatient Visits									
Non-Emergency Visits	120,327	131,799	0.91	185,542	0.65	201,183	0.60	117,528	1.02
Emergency Visits	9,210	16,822	0.55	18,373	0.50	23,507	0.39	8,911	1.03
Full-Time Equivalents (FTEs)									
Administrators	24.0	17.5	1.37	18.2	1.32	18.1	1.32	23.0	1.04
Nurses, Licensed	157.5	232.9	0.68	281.6	0.56	312.2	0.50	138.6	1.14
Ancillary Nursing Personnel	29.9	42.6	0.70	39.5	0.76	44.9	0.67	21.4	1.40
All Other Personnel	391.7	453.0	0.86	649.6	0.60	592.5	0.66	329.0	1.19
Total FTEs	603.1	746.0	0.81	989.0	0.61	967.7	0.62	511.9	1.18
FTEs per 100 Patient Census (Adjusted)									
Administrators	26.3	12.3	2.14	11.4	2.30	9.7	2.70	31.2	0.84
Nurses, Licensed	172.7	163.8	1.05	176.3	0.98	167.7	1.03	187.8	0.92
Ancillary Nursing Personnel	32.8	30.0	1.10	24.8	1.33	24.1	1.36	29.0	1.13
All Other Personnel	429.5	318.6	1.35	406.7	1.06	318.3	1.35	446.0	0.96
Total FTEs	661.3	524.6	1.26	619.1	1.07	519.9	1.27	694.0	0.95
	ontract with:			care-certified S	wing Rede:			Nursery:	

Beds Set Up & Staffed 36
Discharges 1,658
Inpatient Days 3,289

Contract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

Yes No Medicare-certified Swing Beds:Average Beds Used0Discharges0Inpatient Days0

Newborn Nursery:

0 Bassinets 4

0 Total Births 427

0 Newborn Days 793

# 113 Sauk Prairie Healthcare

Prairie du Sac, WI 53578

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	30	768	2,318	21.2%	6.4	3.0
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	2	0	8	25	0.0%	0.1	3.1
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	3	420	890	81.3%	2.4	2.1
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	2	3	35	56	5.1%	0.2	1.6
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	24	0	24.0	Surgical Personnel		8	4	10.1
Physicians & Dentists	20	17	35.2	Radiological Services Personnel		16	13	22.7
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		4	4	6.9
Dental Hygienists	0	0	0.0	Occupational Therapists		1	4	3.4
Registered Nurses	64	97	128.5	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		8	7	13.1
Licensed Practical Nurses	5	1	6.1	Physical Therapy Assistants/Aides		2	3	2.8
Ancillary Nursing Personnel	13	29	29.9	Recreational Therapists		0	0	0.0
Physician Assistants	8	13	16.8	Dietitians & Nutritionists		1	1	1.0
Nurse Practitioners	9	4	11.9	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	10	3	10.0	Social Workers		1	4	3.3
Clinical Nurse Specialists	1	1	1.0	All Other Health Professionals		21	19	35.0
Health Info Mgmt-Administrators/Technicians	3	1	4.0	All Other Personnel		159	85	202.7
Pharmacy Personnel	6	8	10.4					
Clinical Laboratory Personnel	8	3	9.3		Total	404	324	603.1

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 113 Sauk Prairie Healthcare

Prairie du Sac, WI 53578			All GMS Hos	spitals	Analysis Are	а	Volume Gr	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	1 Value	Ratio	6 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$152,047,399	46.9%	48.2%	0.97	43.0%	1.09	44.9%	1.04	45.2%	1.04
Medical Assistance	\$23,325,002	7.2%	14.2%	0.51	12.2%	0.59	18.0%	0.40	7.3%	0.99
Commercial	\$142,064,726	43.8%	32.4%	1.35	35.7%	1.23	32.5%	1.35	45.4%	0.97
All Other	\$6,599,584	2.0%	5.2%	0.39	9.2%	0.22	4.6%	0.45	2.0%	1.00
Deductions as % of Total Gro										
Medicare	\$118,112,804	36.5%	37.1%	0.98	33.3%	1.10	35.8%	1.02	34.4%	1.06
Medical Assistance	\$18,799,906	5.8%	11.2%	0.52	9.7%	0.60	14.0%	0.41	5.8%	1.01
Commercial	\$62,451,816	19.3%	14.9%	1.29	17.9%	1.08	13.9%	1.39	19.9%	0.97
Charity Care	\$2,663,155	0.8%	0.7%	1.13	0.6%	1.32	0.5%	1.54	0.6%	1.33
Bad Debt	\$1,201,841	0.4%	0.8%	0.44	0.9%	0.40	0.8%	0.45	0.3%	1.13
All Other	\$3,473,264	1.1%	3.1%	0.34	5.1%	0.21	2.9%	0.37	0.9%	1.20
Total Deductions	\$206,702,786	63.8%	67.9%	0.94	67.5%	0.95	67.9%	0.94	61.9%	1.03
Other Revenue & Net Gains o										!
Other Revenue as % of Tota		1.3%	6.4%	0.20	3.6%	0.35	6.1%	0.21	1.6%	0.82
Net Gains/Losses as % of N		70.2%	11.1%	6.34	53.3%	1.32	10.0%	7.03	156.0%	0.45
Expenses as % of Total Expenses		10.270							100.0 70	
Salary/Fringe Benefits	\$69,660,474	59.7%	41.6%	1.44	45.0%	1.33	43.9%	1.36	55.5%	1.08
Supplies & Services	\$38,233,803;	32.8%	52.7%	0.62	48.7%	0.67	49.1%	0.67	31.9%	1.03
Capital Component	\$8,813,969	7.6%	5.7%	1.31	6.4%	1.18	6.9%	1.09	12.7%	0.60
Fiscal Statistics	ψ0,013,9091					!.!9		1.09	1.4.7.79	0.00
Operating Margin (%)		1.8%	6.4%	0.28	3.7%	0.48	7.1%	0.25	1.5%	1.20
Total Hospital Net Income (%	6)	5.8%	7.1%	0.20	7.7%	0.76	7.1%	0.23	-2.8%	N/A
Return on Equity (%)	0)	4.1%	3.1%	1.35	3.8%	1.08	2.1%	1.96	-1.8%	N/A
Current Ratio		3.6	2.9	1.33	3.0	1.20	2.176	1.65	3.9	0.93
Days in Net Patient Account	s Peceivable	58.1	85.9	0.68	65.9	0.88	119.9	0.49	62.1	0.93
Average Payment Period	S I Leceivable	52.2	125.5	0.42	98.2	0.53	229.7	0.43	53.9	0.97
Equity Financing (%)		53.4%	57.8%	0.42	50.5%	1.06	53.3%	1.00	51.5%	1.04
Long-Term Debt to Equity R	atio	0.6	0.4	1.66	0.4	1.55	0.5	1.33	0.7	0.89
Times Interest Earned	alio	4.1	12.0	0.34	9.1	0.46	9.1	0.46	-0.3	0.69 N/A
Total Asset Turnover		0.7	0.4	1.59	0.5	1.43	0.3	2.55	0.7	1.03
Average Age of Plant (Years	\	17.7	19.6	0.90	15.8	1.43	25.3	0.70	8.0	2.21
		8.4%		2.14	7.9%		4.1%			0.88
Increase (Decrease) Total N			3.9%		7.9% 64.7%	1.06		2.06	9.6%	
Outpatient Gross Revenue (	% of lotal GPR)	87.7%	67.6%	1.30	04.7 %	1.36	71.5%	1.23	81.8%	1.07
Net Revenue Statistics Inpatient Net Revenue per D	No ob orga	<b>CO 101</b>	¢40.460	0.47	<b>¢04.764</b>	0.42	¢40 206	0.50	¢40.052	0.00
		\$9,124 \$3,693	\$19,469 \$3,859	0.47 0.96	\$21,761	0.42	\$18,306	0.50	\$10,253	0.89
Inpatient Net Revenue per D Outpatient Net Revenue per			\$3,639 \$875		\$4,214	0.88	\$3,976	0.93	\$4,140	0.89
		\$798		0.91	\$819	0.97	\$752	1.06	\$703	1.14
Income State				sets	***			ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$324,036,711		sh Equivalents		\$36,648,909		ent Liabilities			5,070,491
Less Deductions	\$206,702,786		Receivables		\$18,692,209	, .	-Term Debt			0,605,362
Net Patient Revenue	\$117,333,925	Other Rece	eivables		\$0		Liabilities			1,740,801
Plus Other Revenue	\$1,522,483				400 -00 45-	Sub	ototal		\$81	1,416,654
Total Revenue	\$118,856,408		lings & Equipmer	nt (Net)	\$63,509,407		<del> </del>		. ـ ـ ـ ـ ـ	
Less Expenses	\$116,708,246	Other Asse	ets		\$55,977,639		stricted Fund Ba			3,411,510
Non-Operating Gains/Losses	\$5,062,099				<b></b>		icted Fund Balaı			5,306,198
Net Income	\$7,210,261	Total Asset	S		\$174,828,164	Total	Liabilities & Fun	d Balance	\$174	1,828,164

# 302 Ascension All Saints Hospital

3801 Spring Street Racine, WI 53405 262-687-4011 Fiscal Year: Type:

Control:

07/01 to 06/30

County: Analysis Area: Volume Group: Racine Southeastern (2A)

7

GMS General Medical & Surgical

Religious Organization

		All GMS Hospitals		Analysis Area		Volume Group		FY 2023 vs. 202	
				2A		7			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	103.5%	61.5%	1.68	63.8%	1.62	75.8%	1.36	122.2%	0.85
Obstetrics	96.7%	41.1%	2.35	44.7%	0.19	51.5%	1.88	78.2%	1.24
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	55.6%	N/A	0.0%	N/A
Total Hospital	96.2%	61.6%	1.56	63.4%	1.52	70.4%	1.37	133.1%	0.72
Average Census (Patients)									
Adult Medical-Surgical	36.2	24.9	1.45	22.9	1.58	100.5	0.36	40.3	0.90
Obstetrics	8.7	5.0	1.74	5.1	1.71	13.4	0.65	9.4	0.93
Pediatrics	0.0	1.7	N/A	0.0	N/A	4.8	N/A	0.0	N/A
Total Hospital	119.3	44.9	2.66	42.7	2.80	190.9	0.63	147.7	0.81
Average Length of Stay (Days)									
Adult Medical-Surgical	4.9	4.5	1.07	4.3	1.12	4.8	1.01	5.1	0.95
Obstetrics	2.5	2.4	1.02	2.3	1.07	2.5	0.99	2.5	0.99
Pediatrics	0.0	3.8	N/A	0.0	N/A	4.2	N/A	0.0	N/A
Total Hospital	5.3	4.9	1.10	4.5	1.19	5.2	1.03	5.6	0.95
Surgical Operations									
Inpatient	859	989	0.87	1,038	0.83	3,644	0.24	1,267	0.68
Outpatient	3,885	4,208	0.92	4,019	0.97	11,922	0.33	4,146	0.94
Inpatient as % of All Surgeries	18.1%	19.0%	0.95	20.5%	0.88	23.4%	0.77	23.4%	0.77
Outpatient Visits									
Non-Emergency Visits	372,466	131,799	2.83	117,094	3.18	419,931	0.89	393,033	0.95
Emergency Visits	48,867	16,822	2.90	18,746	2.61	42,605	1.15	53,788	0.91
Full-Time Equivalents (FTEs)									
Administrators	40.5	17.5	2.32	14.2	2.86	59.1	0.69	45.6	0.89
Nurses, Licensed	362.7	232.9	1.56	188.0	1.93	886.0	0.41	366.4	0.99
Ancillary Nursing Personnel	75.7	42.6	1.78	37.4	2.03	175.9	0.43	78.1	0.97
All Other Personnel	576.2	453.0	1.27	333.2	1.73	1,728.4	0.33	628.2	0.92
Total FTEs	1,055.2	746.0	1.41	572.8	1.84	2,849.5	0.37	1,118.2	0.94
FTEs per 100 Patient Census (Adjusted)									
Administrators	11.3	12.3	0.92	10.1	1.12	11.2	1.01	11.5	0.99
Nurses, Licensed	101.2	163.8	0.62	134.3	0.75	167.8	0.60	92.1	1.10
Ancillary Nursing Personnel	21.1	30.0	0.71	26.7	0.79	33.3	0.63	19.6	1.08
All Other Personnel	160.8	318.6	0.50	238.0	0.68	327.4	0.49	157.9	1.02
Total FTEs	294.4	524.6	0.56	409.2	0.72	539.8	0.55	281.1	1.05
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	Nursery:	

124
8,190
43,560

ntract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

Yes

Yes

edicare-certified Swing Average Beds Used Discharges Inpatient Days Newborn Nursery:

0 Bassinets 12

0 Total Births 1,211

0 Newborn Days 2,133

# 302 Ascension All Saints Hospital

Racine, WI 53405

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	35	2,713	13,218	103.5%	36.2	4.9
Orthopedic	2	20	1,068	5,591	76.6%	15.3	5.2
Rehabilitation & Physical Medicine	1	14	291	3,759	73.6%	10.3	12.9
Hospice	4	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	4	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	3	0	0	0	0.0%	0.0	0.0
Obstetrics	1	9	1,280	3,178	96.7%	8.7	2.5
Psychiatric	1	18	960	4,962	75.5%	13.6	5.2
Alcoholism/chemical dependency	2	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	3	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	12	373	3,640	83.1%	10.0	9.8
Step-Down (Special Care)	1	12	1,328	6,723	153.5%	18.4	5.1
Neonatal Intensive/Intermediate Care	1	4	177	2,489	170.5%	6.8	14.1
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	38	3	40.5	Surgical Personnel	20	5	21.4
Physicians & Dentists	0	2	1.6	Radiological Services Personnel	36	29	51.1
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	19	19	21.3
Dental Hygienists	0	2	8.0	Occupational Therapists	11	6	12.7
Registered Nurses	256	205	334.8	Occupational Therapy Assistants/Aides	2	3	2.8
Certified Nurse Midwives	0	0	0.0	Physical Therapists	8	9	10.7
Licensed Practical Nurses	10	11	15.6	Physical Therapy Assistants/Aides	2	4	3.4
Ancillary Nursing Personnel	53	78	75.7	Recreational Therapists	1	1	1.5
Physician Assistants	3	1	3.5	Dietitians & Nutritionists	0	0	0.0
Nurse Practitioners	10	6	12.3	Psychologists	0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers	5	5	5.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals	75	50	92.3
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel	130	50	151.9
Pharmacy Personnel	48	33	61.5				
Clinical Laboratory Personnel	1	0	1.0		Total 849	548	1,055.2

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

## 302 Ascension All Saints Hospital

Racine, WI 53405	•		All GMS Hos	spitals	Analysis Are	a	Volume G	oup	FY 2023 vs. 2022	
Selected Financial Statistics		FY 2023	Value	Ratio	2A Value	Ratio	7 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$440,124,230	49.9%	48.2%	1.03	53.0%	0.94	48.7%	1.02	48.5%	1.03
Medical Assistance	\$222,004,719	25.2%	14.2%	1.77	11.4%	2.21	13.0%	1.94	25.2%	1.00
Commercial	\$195,849,447	22.2%	32.4%	0.69	32.8%	0.68	32.4%	0.69	23.9%	0.93
All Other	\$24,543,707	2.8%	5.2%	0.53	2.8%	1.00	5.9%	0.47	2.5%	1.13
Deductions as % of Total Gro										
Medicare	\$323,527,971	36.7%	37.1%	0.99	43.5%	0.84	38.0%	0.96	35.6%	1.03
Medical Assistance	\$162,117,290	18.4%	11.2%	1.64	9.4%	1.96	10.4%	1.76	18.6%	0.99
Commercial	\$92,562,460	10.5%	14.9%	0.70	15.9%	0.66	15.8%	0.66	11.1%	0.94
Charity Care	\$19,200,474	2.2%	0.7%	2.98	0.8%	2.64	0.8%	2.70	2.2%	0.97
Bad Debt	\$11,889,526	1.3%	0.8%	1.59	0.9%	1.50	0.8%	1.74	1.5%	0.90
All Other	\$5,702,221	0.6%	3.1%	0.21	1.8%	0.37	3.4%	0.19	0.6%	1.04
Total Deductions	\$614,999,942	69.7%	67.9%	1.03	72.2%	0.96	69.2%	1.01	69.7%	1.00
Other Revenue & Net Gains o							00.270	!		!
Other Revenue as % of Tota		14.9%	6.4%	2.33	4.3%	3.47	7.4%	2.03	14.5%	1.03
Net Gains/Losses as % of N		0.3%	11.1%	0.03	N/A	N/A	7.6%	0.04	N/A	N/A
Expenses as % of Total Expe						!!//:		0.07		!\//\.
Salary/Fringe Benefits	\$99,646,701	29.7%	41.6%	0.71	38.8%	0.77	40.0%	0.74	31.3%	0.95
Supplies & Services	\$219,214,329;	65.3%	52.7%	1.24	53.3%	1.22	54.9%	1.19	63.5%	1.03
Capital Component										
Fiscal Statistics	\$16,919,547;	5.0%	5.7%	0.88	7.9%	0.64	5.1%	0.99	5.2%	0.97
		6.00/	G 40/	NI/A	9.2%	N/A	E 00/	NI/A	7 20/	0.05
Operating Margin (%)	V )	-6.8%	6.4%	N/A	9.2% 8.1%		5.8%	N/A	-7.2%	0.95
Total Hospital Net Income (9	<b>7</b> 0)	-6.8%	7.1%	N/A		N/A	6.3%	N/A	-3.8%	1.78
Return on Equity (%)		-7.3%	3.1%	N/A	4.9%	N/A	4.7%	N/A	-4.4%	1.64
Current Ratio	B : 11	3.0	2.9	1.04	12.4	0.24	5.7	0.53	1.5	2.00
Days in Net Patient Account	s Receivable	41.6	85.9	0.48	50.4	0.82	57.7	0.72	43.5	0.96
Average Payment Period		28.8	125.5	0.23	31.3	0.92	46.2	0.62	50.0	0.58
Equity Financing (%)		77.6%	57.8%	1.34	85.9%	0.90	72.7%	1.07	69.7%	1.11
Long-Term Debt to Equity R	atio	0.0	0.4	N/A	0.1	N/A	0.2	N/A	0.0	N/A
Times Interest Earned		0.0	12.0	N/A	8.8	N/A	12.2	N/A	0.0	N/A
Total Asset Turnover		1.1	0.4	2.50	0.6	1.75	0.7	1.45	1.1	0.95
Average Age of Plant (Years		7.7	19.6	0.39	11.9	0.64	13.4	0.57	6.3	1.22
Increase (Decrease) Total N		-7.2%	3.9%	N/A	0.8%	N/A	3.5%	N/A	-7.0%	1.03
Outpatient Gross Revenue (	(% of Total GPR)	66.6%	67.6%	0.99	68.7%	0.97	62.1%	1.07	62.9%	1.06
Net Revenue Statistics										
Inpatient Net Revenue per D		\$12,983	\$19,469	0.67	\$14,690	0.88	\$22,156	0.59	\$13,462	0.96
Inpatient Net Revenue per D		\$2,434	\$3,859	0.63	\$3,206	0.76	\$4,083	0.60	\$2,417	1.01
Outpatient Net Revenue per	· Visit	\$411	\$875	0.47	\$746	0.55	\$987	0.42	\$386	1.06
Income State	ement		As	sets		: '	Liabili	ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$882,522,103	Cash & Ca	sh Equivalents		\$9,741	Curre	nt Liabilities			5,338,237
Less Deductions	\$614,999,942		Receivables		\$30,463,160	Long-	Term Debt			\$0
Net Patient Revenue	\$267,522,161	Other Rece			\$17,553,539	. •	Liabilities		\$40	),561,195
Plus Other Revenue	\$46,872,598				. ,,		total			5,899,432
Total Revenue	\$314,394,758	Land, Build	lings & Equipmen	nt (Net)	\$215,905,483	:			,,,,	
Less Expenses	\$335,780,577	Other Asse	•	\ <i>'</i>	\$29,872,879	Unres	stricted Fund Ba	lance	\$227	,905,369
Non-Operating Gains/Losses	-\$63,208				, .,,		icted Fund Bala		+- <b>-</b> -	\$0
Net Income	-\$21,449,027	Total Asset	S		\$293,804,802		Liabilities & Fun		\$293	3,804,801
	Ψ=1,110,021		-		Ţ_00,001,00Z				Ψ=00	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

# 117 Reedsburg Area Medical Center

2000 North Dewey Street Reedsburg, WI 53959 608-524-6487 Fiscal Year: Type: 10/01 to 09/30 GMS County: Analysis Area: Volume Group: Sauk

nalysis Area: Southern (1)

Critical Access Hospital
Control: Other Not-For-Profit

		All GMS Hospitals		Analysis Area		Volume Group		FY 2023 vs	s. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	43.9%	61.5%	0.71	59.9%	0.73	42.9%	1.02	51.0%	0.86
Obstetrics	59.6%	41.1%	1.45	39.5%	0.03	20.5%	2.90	56.6%	1.05
Pediatrics	0.0%	67.0%	N/A	66.9%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	43.9%	61.6%	0.71	61.8%	0.71	39.2%	1.12	50.2%	0.87
Average Census (Patients)			9.1 .1		Yi'.!				
Adult Medical-Surgical	6.6	24.9	0.26	26.8	0.25	9.2	0.71	7.6	0.86
Obstetrics	1.2	5.0	0.24	4.5	0.26	1.1	1.07	1.1	1.05
Pediatrics	0.0	1.7	N/A	2.8	N/A	0.0	N/A	0.0	N/A
Total Hospital	8.3	44.9	0.19	55.6	0.15	12.6	0.66	9.5	0.87
Average Length of Stay (Days)									
Adult Medical-Surgical	3.5	4.5	0.76	4.5	0.77	3.7	0.93	4.1	0.86
Obstetrics	2.0	2.4	0.84	2.6	0.79	2.0	1.00	1.9	1.05
Pediatrics	0.0	3.8	N/A	4.6	N/A	2.0	N/A	0.0	N/A
Total Hospital	3.2	4.9	0.66	5.1	0.64	3.8	0.85	3.7	0.88
Surgical Operations			0.00						
Inpatient	109	989	0.11	948	0.12	224	0.49	139	0.78
Outpatient	2,138	4,208	0.51	4,423	0.48	2,033	1.05	2,306	0.93
Inpatient as % of All Surgeries	4.9%	19.0%	0.25	17.6%	0.27	9.9%	0.49	5.7%	0.85
Outpatient Visits			<del></del>						
Non-Emergency Visits	100,826	131,799	0.76	185,542	0.54	77,115	1.31	106,360	0.95
Emergency Visits	10,233	16,822	0.61	18,373	0.56	11,550	0.89	10,049	1.02
Full-Time Equivalents (FTEs)									
Administrators	6.0	17.5	0.34	18.2	0.33	10.6	0.57	5.6	1.07
Nurses, Licensed	146.3	232.9	0.63	281.6	0.52	97.4	1.50	148.3	0.99
Ancillary Nursing Personnel	45.2	42.6	1.06	39.5	1.14	15.0	3.02	33.1	1.36
All Other Personnel	324.1	453.0	0.72	649.6	0.50	210.0	1.54	326.8	0.99
Total FTEs	521.6	746.0	0.70	989.0	0.53	333.0	1.57	513.9	1.01
FTEs per 100 Patient Census (Adjusted)									
Administrators	9.2	12.3	0.75	11.4	0.81	15.0	0.62	8.6	1.07
Nurses, Licensed	225.4	163.8	1.38	176.3	1.28	138.1	1.63	227.9	0.99
Ancillary Nursing Personnel	69.6	30.0	2.32	24.8	2.81	21.2	3.28	50.9	1.37
All Other Personnel	499.5	318.6	1.57	406.7	1.23	297.9	1.68	502.1	0.99
Total FTEs	803.8	524.6	1.53	619.1	1.30	472.2	1.70	789.5	1.02
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	Nursery:	
Reds Set Up & Staffed 10	Health Maintenance	2		Average Reds Used 1			Bassinets 2		

Beds Set Up & Staffed 19
Discharges 946
Inpatient Days 3,044

ontract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

Yes Yes dicare-certified Swing Beds: Average Beds Used Discharges Inpatient Days Newborn Nursery:
1 Bassinets
11 Total Births
150 Newborn Days

2 206 383

# **117 Reedsburg Area Medical Center** Reedsburg, WI 53959

-		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	09/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	15	692	2,401	43.9%	6.6	3.5
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	5	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	2	214	435	59.6%	1.2	2.0
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	2	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	2	40	208	28.5%	0.6	5.2
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	6	0	6.0	Surgical Personnel	4	2	5.0
Physicians & Dentists	12	4	14.6	Radiological Services Personnel	10	8	13.0
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	3	2	3.4
Dental Hygienists	0	0	0.0	Occupational Therapists	4	0	4.0
Registered Nurses	74	68	115.6	Occupational Therapy Assistants/Aides	0	0	0.0
Certified Nurse Midwives	1	0	1.0	Physical Therapists	9	0	9.0
Licensed Practical Nurses	9	5	12.4	Physical Therapy Assistants/Aides	1	0	1.0
Ancillary Nursing Personnel	21	41	45.2	Recreational Therapists	0	0	0.0
Physician Assistants	3	6	4.9	Dietitians & Nutritionists	2	0	2.0
Nurse Practitioners	9	6	12.3	Psychologists	0	0	0.0
Certified Registered Nurse Anesthetists	5	0	5.0	Social Workers	2	0	2.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals	15	23	28.6
Health Info Mgmt-Administrators/Technicians	13	1	14.1	All Other Personnel	142	41	168.1
Pharmacy Personnel	27	13	32.4				
Clinical Laboratory Personnel	7	6	10.6	-	Total 385	233	521.6

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

## 117 Reedsburg Area Medical Center

117 Reedsburg Area Medical Co Reedsburg, WI 53959			All GMS Hos	spitals	Analysis Are	а	Volume Gr	roup	FY 2023 vs. 2022	
Selected Financial Statistics		FY 2023	Value	Ratio	1 Value	Ratio	4 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$84,808,033	52.1%	48.2%	1.08	43.0%	1.21	47.9%	1.09	52.3%	1.00
Medical Assistance	\$23,888,496	14.7%	14.2%	1.03	12.2%	1.21	13.8%	1.06	14.2%	1.04
Commercial	\$49,318,752	30.3%	32.4%	0.94	35.7%	0.85	33.5%	0.90	31.0%	0.98
All Other	\$4,842,107	3.0%	5.2%	0.57	9.2%	0.32	4.8%	0.62	2.5%	1.18
Deductions as % of Total Gros	ss Patient Revenue									
Medicare	\$38,542,623	23.7%	37.1%	0.64	33.3%	0.71	33.7%	0.70	23.1%	1.03
Medical Assistance	\$17,379,914	10.7%	11.2%	0.95	9.7%	1.10	10.5%	1.02	8.9%	1.20
Commercial	\$20,082,625	12.3%	14.9%	0.83	17.9%	0.69	14.1%	0.87	14.7%	0.84
Charity Care	\$2,109,406	1.3%	0.7%	1.77	0.6%	2.09	0.6%	2.12	1.1%	1.14
Bad Debt	\$399,047	0.2%	0.8%	0.29	0.9%	0.27	1.0%	0.24	0.5%	0.50
All Other	\$795,236	0.5%	3.1%	0.16	5.1%	0.10	2.9%	0.17	0.5%	0.92
Total Deductions	\$79,308,851	48.7%	67.9%	0.72	67.5%	0.72	62.8%	0.78	48.9%	1.00
Other Revenue & Net Gains o										
Other Revenue as % of Tota		18.7%	6.4%	2.93	3.6%	5.17	6.2%	3.00	13.3%	1.41
Net Gains/Losses as % of N		40.8%	11.1%	3.69	53.3%	0.77	28.7%	1.42	390.1%	0.10
Expenses as % of Total Exper							<del></del>			
Salary/Fringe Benefits	\$54,855,538	54.9%	41.6%	1.32	45.0%	1.22	47.2%	1.16	53.3%	1.03
Supplies & Services	\$38,523,904	38.6%	52.7%	0.73	48.7%	0.79	46.1%	0.84	39.9%	0.97
Capital Component	\$6,464,304	6.5%	5.7%	1.13	6.4%	1.02	6.7%	0.97	6.7%	0.96
Fiscal Statistics										
Operating Margin (%)		2.9%	6.4%	0.45	3.7%	0.77	6.7%	0.43	6.4%	0.45
Total Hospital Net Income (%	6)	4.8%	7.1%	0.67	7.7%	0.62	9.1%	0.53	-2.4%	N/A
Return on Equity (%)	-,	4.4%	3.1%	1.44	3.8%	1.16	4.6%	0.96	-2.0%	N/A
Current Ratio		3.1	2.9	1.07	3.0	1.01	14.3	0.22	3.1	0.98
Days in Net Patient Accounts	s Receivable	40.1	85.9	0.47	65.9	0.61	49.3	0.81	46.2	0.87
Average Payment Period		70.0	125.5	0.56	98.2	0.71	35.0	2.00	67.1	1.04
Equity Financing (%)		56.2%	57.8%	0.97	50.5%	1.11	57.4%	0.98	54.0%	1.04
Long-Term Debt to Equity Ra	atio	0.5	0.4	1.19	0.4	1.11	0.1	3.63	0.6	0.84
Times Interest Earned	atio	4.2	12.0	0.35	9.1	0.46	16.7	0.25	-0.6	N/A
Total Asset Turnover		0.9	0.4	2.11	0.5	1.89	0.5	1.83	0.9	0.98
Average Age of Plant (Years	1	9.8	19.6	0.50	15.8	0.62	11.3	0.87	9.0	1.08
Increase (Decrease) Total N		-3.9%	3.9%	N/A	7.9%	N/A	3.0%	N/A	8.7%	N/A
Outpatient Gross Revenue (		87.1%	67.6%	1.29	64.7%	1.35	82.2%	1.06	85.3%	1.02
Net Revenue Statistics	70 OI 10tal OI 117	97.179	07.070				02.270			1.02
Inpatient Net Revenue per D	)ischarge	\$13,211	\$19,469	0.68	\$21,761	0.61	\$12,086	1.09	\$16,047	0.82
Inpatient Net Revenue per D		\$3,957	\$3,859	1.03	\$4,214	0.94	\$3,093	1.28	\$4,292	0.92
Outpatient Net Revenue per		\$642	\$875	0.73	\$819	0.78	\$740	0.87	\$621	1.03
		ψ04Z			φοισ	:				1.00
Income State		C 0 C-		sets	<b>#007.000</b>			ties & Fun	d Balances	240 440
Gross Patient Revenue (GPR)	\$162,857,388		sh Equivalents		\$927,662		nt Liabilities			3,318,149
Less Deductions	\$79,308,851		Receivables		\$9,188,106		Term Debt			9,694,565
Net Patient Revenue	\$83,548,537	Other Rece	eivables		\$7,916,216		Liabilities			,910,144
Plus Other Revenue	\$19,268,392			4 (81-4)	<b>#47.044.04</b>	Sub	total		\$49	9,922,858
Total Revenue	\$102,816,929		lings & Equipmen	it (Net)	\$47,214,817	:			***	050 000
Less Expenses	\$99,843,747	Other Asse	eis		\$48,626,945		stricted Fund Ba			3,950,888
Non-Operating Gains/Losses	\$2,049,275	·			<b>6440.373.7</b> :-		icted Fund Balaı			\$609,648
Net Income	\$5,022,457	Total Asset	S		\$113,873,746	otal	Liabilities & Fun	d Balance	\$113	3,873,746

# 118 Aspirus Rhinelander Hospital

2251 North Shore Dr Rhinelander, WI 54501

Inpatient Days

11,713

Preferred Provider

Organization (PPO)

715-361-2000

Fiscal Year: Type:

Control:

07/01 to 06/30

Inpatient Days

0

433

**Newborn Days** 

Other Not-For-Profit

GMS

General Medical & Surgical

County: Analysis Area: Oneida North Central (6)

Volume Group:

		• • • • • • • • • • • • • • • • • • • •	• • •						
		All GMS Ho	GMS Hospitals Analysis Are		Area	Volume G	roup	FY 2023 v	vs. 2022
		2 2	1	6		6	~r	<b></b>	
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	101.1%	61.5%	1.65	56.9%	1.78	62.5%	1.62	87.7%	1.15
Obstetrics	22.3%	41.1%	0.54	33.7%	0.04	35.5%	0.63	21.6%	1.03
Pediatrics	0.0%	67.0%	N/A	64.1%	N/A	90.3%	N/A	0.0%	N/A
Total Hospital	65.5%	61.6%	1.06	51.1%	1.28	61.3%	1.07	68.1%	0.96
Average Census (Patients)									
Adult Medical-Surgical	14.2	24.9	0.57	14.9	0.95	27.9	0.51	13.2	1.08
Obstetrics	1.3	5.0	0.27	3.0	0.44	4.2	0.32	1.3	1.03
Pediatrics	0.0	1.7	N/A	2.6	N/A	3.6	N/A	0.0	N/A
Total Hospital	32.1	44.9	0.71	28.6	1.12	54.3	0.59	31.3	1.02
Average Length of Stay (Days)									
Adult Medical-Surgical	4.4	4.5	0.97	4.7	0.95	4.4	1.00	4.4	1.01
Obstetrics	2.0	2.4	0.84	2.4	0.86	2.4	0.84	2.1	0.98
Pediatrics	0.0	3.8	N/A	4.1	N/A	3.4	N/A	0.0	N/A
Total Hospital	4.6	4.9	0.95	4.1	1.12	4.7	0.98	4.8	0.97
Surgical Operations									
Inpatient	489	989	0.49	1,050	0.47	1,120	0.44	506	0.97
Outpatient	4,067	4,208	0.97	4,075	1.00	5,321	0.76	3,921	1.04
Inpatient as % of All Surgeries	10.7%	19.0%	0.56	20.5%	0.52	17.4%	0.62	11.4%	0.94
Outpatient Visits									
Non-Emergency Visits	72,550	131,799	0.55	89,194	0.81	201,183	0.36	56,346	1.29
Emergency Visits	14,452	16,822	0.86	12,167	1.19	23,507	0.61	20,199	0.72
Full-Time Equivalents (FTEs)									
Administrators	18.6	17.5	1.07	21.2	0.88	18.1	1.03	26.0	0.72
Nurses, Licensed	116.1	232.9	0.50	219.5	0.53	312.2	0.37	211.8	0.55
Ancillary Nursing Personnel	17.7	42.6	0.42	62.9	0.28	44.9	0.39	22.9	0.77
All Other Personnel	157.5	453.0	0.35	424.5	0.37	592.5	0.27	296.5	0.53
Total FTEs	309.9	746.0	0.42	728.1	0.43	967.7	0.32	557.3	0.56
FTEs per 100 Patient Census (Ad	ljusted)								
Administrators	8.2	12.3	0.67	16.3	0.50	9.7	0.84	14.9	0.55
Nurses, Licensed	51.1	163.8	0.31	168.3	0.30	167.7	0.30	121.7	0.42
Ancillary Nursing Personnel	7.8	30.0	0.26	48.2	0.16	24.1	0.32	13.2	0.59
All Other Personnel	69.3	318.6	0.22	325.5	0.21	318.3	0.22	170.4	0.41
Total FTEs	136.4	524.6	0.26	558.3	0.24	519.9	0.26	320.3	0.43
Total Hospital:	Contract with:	Medicare-certified Swing Bed							
Beds Set Up & Staffed	49 Health Maintenance	Vaa		verage Beds Us	ed	0	Bassi		8
Discharges 2	,530 Organization (HM	O) <sup>Yes</sup>		ischarges		0	Total	Births	229
In a stinut Davis	740		1.			^	N I I-	D	400

Yes

# **118 Aspirus Rhinelander Hospital** Rhinelander, WI 54501

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	14	1,169	5,168	101.1%	14.2	4.4
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	6	241	489	22.3%	1.3	2.0
Psychiatric	1	10	417	2,137	58.5%	5.9	5.1
Alcoholism/chemical dependency	2	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	6	170	1,249	57.0%	3.4	7.3
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	13	529	2,670	56.3%	7.3	5.0
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	12	12	18.6	Surgical Personnel		0	0	0.0
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		17	4	19.7
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		4	2	4.9
Dental Hygienists	0	0	0.0	Occupational Therapists		2	5	6.0
Registered Nurses	88	41	113.1	Occupational Therapy Assistants/Aides		2	0	2.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		5	1	5.8
Licensed Practical Nurses	3	0	3.0	Physical Therapy Assistants/Aides		1	2	2.5
Ancillary Nursing Personnel	12	9	17.7	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		7	0	7.0
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		20	9	25.2
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		36	26	46.4
Pharmacy Personnel	17	10	24.8					
Clinical Laboratory Personnel	6	0	6.0		Total	234	130	309.9

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

## 118 Aspirus Rhinelander Hospital

Rhinelander, WI 54501			All GMS Hos	spitals	Analysis Are	a	Volume Gr	oup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	6 Value	Ratio	6 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$288,086,324	48.6%	48.2%	1.01	51.9%	0.94	44.9%	1.08	48.3%	1.01
Medical Assistance	\$90,862,678	15.3%	14.2%	1.08	13.6%	1.13	18.0%	0.85	15.2%	1.01
Commercial	\$176,414,810	29.8%	32.4%	0.92	28.8%	1.03	32.5%	0.91	30.1%	0.99
All Other	\$37,077,419	6.3%	5.2%	1.20	5.7%	1.09	4.6%	1.38	6.4%	0.98
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$228,341,035	38.5%	37.1%	1.04	38.3%	1.01	35.8%	1.08	36.7%	1.05
Medical Assistance	\$72,216,398	12.2%	11.2%	1.09	10.8%	1.13	14.0%	0.87	11.3%	1.08
Commercial	\$57,571,944	9.7%	14.9%	0.65	10.2%	0.96	13.9%	0.70	9.7%	1.00
Charity Care	\$3,993,478	0.7%	0.7%	0.92	0.5%	1.40	0.5%	1.26	0.7%	0.93
Bad Debt	\$2,459,425	0.4%	0.8%	0.49	0.7%	0.62	0.8%	0.50	1.6%	0.26
All Other	\$27,564,011	4.7%	3.1%	1.49	3.7%	1.25	2.9%	1.61	4.4%	1.05
Total Deductions	\$392,146,291	66.2%	67.9%	0.97	64.1%	1.03	67.9%	0.97	64.4%	1.03
Other Revenue & Net Gains o										
Other Revenue as % of Tota		7.4%	6.4%	1.16	3.3%	2.25	6.1%	1.22	4.9%	1.51
Net Gains/Losses as % of N	let Income	N/A	11.1%	N/A	43.0%	N/A	10.0%	N/A	N/A	N/A
Expenses as % of Total Expenses										
Salary/Fringe Benefits	\$108,223,263	48.2%	41.6%	1.16	38.8%	1.24	43.9%	1.10	49.5%	0.97
Supplies & Services	\$102,294,968	45.6%	52.7%	0.87	56.2%	0.81	49.1%	0.93	46.0%	0.99
Capital Component	\$13,937,799	6.2%	5.7%	1.08	4.9%	1.26	6.9%	0.90	4.5%	1.38
Fiscal Statistics										
Operating Margin (%)		-3.8%	6.4%	N/A	1.4%	N/A	7.1%	N/A	-7.4%	0.51
Total Hospital Net Income (%	%)	-3.8%	7.1%	N/A	2.5%	N/A	7.8%	N/A	-7.4%	0.51
Return on Equity (%)	3)	-7.2%	3.1%	N/A	0.6%	N/A	2.1%	N/A	-10.9%	0.66
Current Ratio		9.3	2.9	3.25	1.0	8.94	2.2	4.23	2.6	3.57
Days in Net Patient Account	s Receivable	44.5	85.9	0.52	174.2	0.26	119.9	0.37	57.7	0.77
Average Payment Period		6.1	125.5	0.05	378.0	0.02	229.7	0.03	25.9	0.24
Equity Financing (%)		44.2%	57.8%	0.77	34.7%	1.27	53.3%	0.83	36.3%	1.22
Long-Term Debt to Equity R	atio	1.2	0.4	3.01	1.1	1.04	0.5	2.41	1.4	0.83
Times Interest Earned		-2.9	12.0	N/A	5.7	N/A	9.1	N/A	-7.8	0.37
Total Asset Turnover		1.9	0.4	4.44	0.2	8.58	0.3	7.12	1.5	1.29
Average Age of Plant (Years	:)	1.4	19.6	0.07	39.8	0.04	25.3	0.06	1.6	0.88
Increase (Decrease) Total N		26.4%	3.9%	6.68	3.0%	8.71	4.1%	6.43	57.5%	0.46
Outpatient Gross Revenue (		85.9%	67.6%	1.27	73.4%	1.17	71.5%	1.20	82.0%	1.05
Net Revenue Statistics	, , , , , , , , , , , , , , , , , , ,							<del></del>		
Inpatient Net Revenue per D	)ischarge	\$8,707	\$19,469	0.45	\$16,243	0.54	\$18,306	0.48	\$10,610	0.82
Inpatient Net Revenue per D		\$1,881	\$3,859	0.49	\$3,215	0.58	\$3,976	0.47	\$2,216	0.85
Outpatient Net Revenue per		\$2,077	\$875	2.37	\$1,234	1.68	\$752	2.76	\$1,832	1.13
Income State		ψ2,011		sets	Ψ1,20+	;			d Balances	1.10
Gross Patient Revenue (GPR)	\$592,441,230	Cach & Ca	sh Equivalents	5612	\$494,353	Curre	nt Liabilities	lies & Full		3,593,209
Less Deductions	\$392,146,291		Receivables		\$24,430,120		Term Debt			9,510,102
Net Patient Revenue	\$200,294,939	Other Rece			\$3,250,976	,	· Liabilities			\$479,260
Plus Other Revenue	\$16,001,792	: Outer Nece	PINGDICS		ψυ,Ζυυ,970		ototal			3,582,571
Total Revenue	\$16,001,792	Land Ruile	lings & Equipmen	nt (Not)	\$78,747,944	Sul	notal		φοσ	,302,371
Less Expenses		The state of the s	•	ir (iner)	\$7,088,536	Unro	stricted Fund Po	lance	¢ E C	,429,358
	\$224,456,030 \$4,353	· · · · · · · · · · · · · · · · · · ·		φ1,000,030	536 Unrestricted Fund Balance Restricted Fund Balance		φου			
Non-Operating Gains/Losses	\$4,353 \$8,154,045	Total Asset	C		¢114 011 020		icted Fund Balai Liabilities & Fun		<b>644</b>	\$0 1 011 020
Net Income	-\$8,154,945	Total Asset	5		\$114,011,929	iotal	LIADIIILIES & FUN	u balance	\$114	1,011,929

#### 119 Marshfield Medical Center - Rice Lake

FTEs per 100 Patient Census (Adjusted) Administrators

Nurses, Licensed

All Other Personnel

Total FTEs

**Ancillary Nursing Personnel** 

1700 West Stout Street Rice Lake, WI 54868 715-234-1515 Fiscal Year: Type:

Control:

01/01 to 12/31 GMS

Other Not-For-Profit

County: Analysis Area:

9.7

167.7

24.1

318.3

519.9

0.15

0.45

0.36

0.49

0.47

2.0

8.2

85.7

155.7

251.5

0.72

0.89

1.05

1.01

0.97

Barron

General Medical & Surgical V

lysis Area: West Central (5A)

Volume Group:

		All GMS Ho	spitals	Analysis Area 5A		Volume Group 6		FY 2023 vs. 2022	
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	69.0%	61.5%	1.12	56.8%	1.22	62.5%	1.10	45.3%	1.52
Obstetrics	100.7%	41.1%	2.45	34.7%	0.06	35.5%	2.84	22.7%	4.44
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	90.3%	N/A	0.0%	N/A
Total Hospital	76.0%	61.6%	1.23	54.3%	1.40	61.3%	1.24	41.0%	1.85
Average Census (Patients)									
Adult Medical-Surgical	10.3	24.9	0.42	12.6	0.82	27.9	0.37	12.2	0.85
Obstetrics	2.0	5.0	0.40	2.6	0.77	4.2	0.48	1.8	1.11
Pediatrics	0.0	1.7	N/A	0.0	N/A	3.6	N/A	0.0	N/A
Total Hospital	14.4	44.9	0.32	18.5	0.78	54.3	0.27	16.4	0.88
Average Length of Stay (Days)									
Adult Medical-Surgical	3.7	4.5	0.81	4.3	0.85	4.4	0.83	4.2	0.86
Obstetrics	2.1	2.4	0.86	2.3	0.92	2.4	0.87	2.0	1.03
Pediatrics	0.0	3.8	N/A	0.0	N/A	3.4	N/A	0.0	N/A
Total Hospital	3.4	4.9	0.71	4.4	0.78	4.7	0.73	3.9	0.89
Surgical Operations									
Inpatient	239	989	0.24	358	0.67	1,120	0.21	275	0.87
Outpatient	4,609	4,208	1.10	2,715	1.70	5,321	0.87	4,533	1.02
Inpatient as % of All Surgeries	4.9%	19.0%	0.26	11.6%	0.42	17.4%	0.28	5.7%	0.86
Outpatient Visits									
Non-Emergency Visits	69,861	131,799	0.53	80,185	0.87	201,183	0.35	84,533	0.83
Emergency Visits	13,361	16,822	0.79	8,854	1.51	23,507	0.57	14,714	0.91
Full-Time Equivalents (FTEs)									
Administrators	2.0	17.5	0.11	10.4	0.19	18.1	0.11	3.0	0.67
Nurses, Licensed	107.2	232.9	0.46	132.4	0.81	312.2	0.34	130.4	0.82
Ancillary Nursing Personnel	12.1	42.6	0.28	20.9	0.58	44.9	0.27	12.4	0.97
All Other Personnel	220.2	453.0	0.49	273.9	0.80	592.5	0.37	236.7	0.93
Total FTEs	341.5	746.0	0.46	437.6	0.78	967.7	0.35	382.4	0.89

Total Hospital:		Contract with:		Medicare-certified Swing Beds:		Newborn Nursery:	
Beds Set Up & Staffed	19	Health Maintenance		Average Beds Used	0	Bassinets	1
Discharges	1,539	Organization (HMO)	Yes	Discharges	0	Total Births	348
Inpatient Days	5,274	Preferred Provider Organization (PPO)	Yes	Inpatient Days	0	Newborn Days	636

12.3

163.8

30.0

318.6

524.6

1.4

76.2

156.6

242.8

8.6

0.12

0.47

0.29

0.49

0.46

13.2

167.9

347.5

555.1

26.5

0.11

0.45

0.32

0.45

0.44

## 119 Marshfield Medical Center - Rice Lake

Rice Lake, WI 54868

Rice Lake, WI 54000	Level of	Beds Set Up & Staffed	Discharges &	Patient Days	Occupancy	Average Census	Average Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	15	1,030	3,777	69.0%	10.3	3.7
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	2	352	735	100.7%	2.0	2.1
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	1	2	157	762	104.4%	2.1	4.9
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0
Burn Care	3	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	3	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0_	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	2	0	2.0	Surgical Personnel		5	2	5.0
Physicians & Dentists	16	12	17.4	Radiological Services Personnel		19	8	21.6
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		9	1	9.0
Dental Hygienists	0	0	0.0	Occupational Therapists		4	1	4.8
Registered Nurses	65	74	95.2	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		7	4	7.8
Licensed Practical Nurses	1	0	1.0	Physical Therapy Assistants/Aides		1	0	1.0
Ancillary Nursing Personnel	6	18	12.1	Recreational Therapists		0	0	0.0
Physician Assistants	2	3	2.8	Dietitians & Nutritionists		2	2	2.0
Nurse Practitioners	6	1	6.8	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	4	4	4.1	Social Workers		0	3	2.1
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		45	37	60.6
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		35	28	38.5
Pharmacy Personnel	14	10	15.5					
Clinical Laboratory Personnel	12	5	15.2		Total	267	223	341.5

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

## 119 Marshfield Medical Center - Rice Lake

Rice Lake, WI 54868	Tuos Lune		All GMS Hos	spitals	Analysis Are	a			FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	5A Value	Ratio	6 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$173,739,503	54.2%	48.2%	1.13	51.7%	1.05	44.9%	1.21	54.4%	1.00
Medical Assistance	\$39,742,927	12.4%	14.2%	0.87	12.2%	1.02	18.0%	0.69	11.9%	1.04
Commercial	\$78,497,921	24.5%	32.4%	0.76	31.5%	0.78	32.5%	0.75	23.9%	1.03
All Other	\$28,332,416	8.8%	5.2%	1.69	4.7%	1.90	4.6%	1.94	9.9%	0.90
Deductions as % of Total Gros	ss Patient Revenue									
Medicare	\$119,639,862	37.4%	37.1%	1.01	34.8%	1.07	35.8%	1.04	38.3%	0.97
Medical Assistance	\$33,038,883	10.3%	11.2%	0.92	8.8%	1.17	14.0%	0.73	10.1%	1.02
Commercial	\$26,283,144	8.2%	14.9%	0.55	10.5%	0.78	13.9%	0.59	7.0%	1.18
Charity Care	\$212,471	0.1%	0.7%	0.09	0.4%	0.18	0.5%	0.12	0.3%	0.21
Bad Debt	\$3,365,984	1.1%	0.8%	1.24	1.1%	0.92	0.8%	1.26	0.8%	1.32
All Other	\$15,430,591	4.8%	3.1%	1.54	3.0%	1.58	2.9%	1.67	6.3%	0.76
Total Deductions	\$197,970,935	61.8%	67.9%	0.91	58.7%	1.05	67.9%	0.91	62.8%	0.98
Other Revenue & Net Gains of										
Other Revenue as % of Tota		0.5%	6.4%	0.07	4.2%	0.11	6.1%	0.08	0.6%	0.80
Net Gains/Losses as % of N	et Income	N/A	11.1%	N/A	33.8%	N/A	10.0%	N/A	N/A	N/A
Expenses as % of Total Exper	1ses									
Salary/Fringe Benefits	\$43,788,180	35.5%	41.6%	0.85	48.8%	0.73	43.9%	0.81	38.3%	0.93
Supplies & Services	\$73,610,141	59.6%	52.7%	1.13	46.5%	1.28	49.1%	1.21	57.5%	1.04
Capital Component	\$6,099,873	4.9%	5.7%	0.86	4.7%	1.05	6.9%	0.71	4.2%	1.17
Fiscal Statistics										
Operating Margin (%)		-0.5%	6.4%	N/A	4.9%	N/A	7.1%	N/A	-15.8%	0.03
Total Hospital Net Income (%	6)	-0.5%	7.1%	N/A	7.2%	N/A	7.8%	N/A	-12.6%	0.04
Return on Equity (%)		0.0%	3.1%	N/A	1.3%	N/A	2.1%	N/A	-0.5%	0.04
Current Ratio		0.9	2.9	0.31	1.1	0.79	2.2	0.40	1.5	0.59
Days in Net Patient Accounts	s Receivable	807.4	85.9	9.40	210.1	3.84	119.9	6.74	1,080.9	0.75
Average Payment Period		2,075.7	125.5	16.54	460.7	4.51	229.7	9.04	1,170.6	1.77
Equity Financing (%)		31.3%	57.8%	0.54	38.6%	0.81	53.3%	0.59	37.8%	0.83
Long-Term Debt to Equity Ra	atio	1.3	0.4	3.31	0.9	1.42	0.5	2.65	1.2	1.09
Times Interest Earned		0.5	12.0	0.04	22.9	0.02	9.1	0.06	-17.4	N/A
Total Asset Turnover		0.0	0.4	0.10	0.2	0.24	0.3	0.16	0.0	1.16
Average Age of Plant (Years	3)	215.6	19.6	11.02	56.0	3.85	25.3	8.54	208.7	1.03
Increase (Decrease) Total N	et Patient Revenue	9.5%	3.9%	2.42	7.4%	1.29	4.1%	2.33	-31.9%	N/A
Outpatient Gross Revenue (	% of Total GPR)	89.7%	67.6%	1.33	76.6%	1.17	71.5%	1.26	89.3%	1.00
Net Revenue Statistics										
Inpatient Net Revenue per D	)ischarge	\$10,450	\$19,469	0.54	\$17,024	0.61	\$18,306	0.57	\$11,368	0.92
Inpatient Net Revenue per D	)ay	\$3,040	\$3,859	0.79	\$3,633	0.84	\$3,976	0.76	\$2,957	1.03
Outpatient Net Revenue per	Visit	\$1,317	\$875	1.51	\$979	1.35	\$752	1.75	\$972	1.36
Income State	ement		As	sets		:	Liabili	ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$320,312,767	Cash & Ca	sh Equivalents		-\$12,808,371	Curre	ent Liabilities		\$676	3,370,414
Less Deductions	\$197,970,935		Receivables		\$270,627,028	Long-	-Term Debt			2,290,701
Net Patient Revenue	\$122,341,832	Other Rece			\$219,577,908		· Liabilities			,289,257
Plus Other Revenue	\$589,463						ototal			9,950,372
Total Revenue	\$122,931,295	Land, Build	lings & Equipmer	nt (Net)	\$1,113,004,986	:				
Less Expenses	\$123,498,194	Other Asse		. ,	\$1,293,275,930	Unres	stricted Fund Ba	lance	\$903	3,727,111
Non-Operating Gains/Losses	\$3,709	:				Restr	icted Fund Bala	nce		5,027,856
Net Income	-\$563,189	Total Asset	S		\$2,883,677,481	Total	Liabilities & Fun	d Balance		3,677,483
	. , , ,				. , , .				. ,	

120 The Richland Hospital Inc

333 East Second Street Richland Center, WI 53581

608-647-6321

Fiscal Year: Type:

Control:

01/01 to 12/31

GMS Critical Access Hospital

Other Not-For-Profit

Analysis Area:

County:

Richland Southern (1)

Volume Group: 4

		All GMS Hospitals		Analysis	Analysis Area		roup	FY 2023 vs. 2022	
				1		4			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	38.6%	61.5%	0.63	59.9%	0.64	42.9%	0.90	42.6%	0.91
Obstetrics	17.2%	41.1%	0.42	39.5%	0.02	20.5%	0.84	20.3%	0.85
Pediatrics	0.0%	67.0%	N/A	66.9%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	34.7%	61.6%	0.56	61.8%	0.56	39.2%	0.88	38.9%	0.89
Average Census (Patients)									
Adult Medical-Surgical	6.9	24.9	0.28	26.8	0.26	9.2	0.75	7.7	0.91
Obstetrics	0.7	5.0	0.14	4.5	0.15	1.1	0.62	8.0	0.85
Pediatrics	0.0	1.7	N/A	2.8	N/A	0.0	N/A	0.0	N/A
Total Hospital	8.7	44.9	0.19	55.6	0.16	12.6	0.69	9.7	0.89
Average Length of Stay (Days)									
Adult Medical-Surgical	3.7	4.5	0.81	4.5	0.82	3.7	0.99	4.1	0.91
Obstetrics	1.8	2.4	0.73	2.6	0.69	2.0	0.87	1.9	0.92
Pediatrics	0.0	3.8	N/A	4.6	N/A	2.0	N/A	0.0	N/A
Total Hospital	3.5	4.9	0.72	5.1	0.69	3.8	0.93	3.9	0.91
Surgical Operations									
Inpatient	193	989	0.20	948	0.20	224	0.86	214	0.90
Outpatient	1,873	4,208	0.45	4,423	0.42	2,033	0.92	1,442	1.30
Inpatient as % of All Surgeries	9.3%	19.0%	0.49	17.6%	0.53	9.9%	0.94	12.9%	0.72
Outpatient Visits									
Non-Emergency Visits	53,689	131,799	0.41	185,542	0.29	77,115	0.70	51,298	1.05
Emergency Visits	7,409	16,822	0.44	18,373	0.40	11,550	0.64	7,400	1.00
Full-Time Equivalents (FTEs)									
Administrators	4.0	17.5	0.23	18.2	0.22	10.6	0.38	4.0	1.00
Nurses, Licensed	85.0	232.9	0.37	281.6	0.30	97.4	0.87	85.0	1.00
Ancillary Nursing Personnel	10.5	42.6	0.25	39.5	0.27	15.0	0.70	10.6	0.99
All Other Personnel	264.5	453.0	0.58	649.6	0.41	210.0	1.26	266.6	0.99
Total FTEs	364.0	746.0	0.49	989.0	0.37	333.0	1.09	366.2	0.99
FTEs per 100 Patient Census (Adjusted)									
Administrators	5.5	12.3	0.45	11.4	0.48	15.0	0.37	7.2	0.77
Nurses, Licensed	117.2	163.8	0.72	176.3	0.66	138.1	0.85	152.1	0.77
Ancillary Nursing Personnel	14.5	30.0	0.48	24.8	0.58	21.2	0.68	18.9	0.77
All Other Personnel	364.5	318.6	1.14	406.7	0.90	297.9	1.22	476.8	0.76
Total FTEs	501.7	524.6	0.96	619.1	0.81	472.2	1.06	654.9	0.77
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn Nursery:		

Beds Set Up & Staffed 25
Discharges 902
Inpatient Days 3,168

ntract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

No No

Medicare-certified Swing Beds: Average Beds Used Discharges Inpatient Days Newborn Nursery:
1 Bassinets
30 Total Births
234 Newborn Days

4 132 207

# **120 The Richland Hospital Inc** Richland Center, WI 53581

		Beds Set Up				Average	Average	
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay	
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)	
General Medical-Surgical								
Adult Medical-Surgical, Acute	2	18	684	2,534	38.6%	6.9	3.7	
Orthopedic	2	0	0	0	0.0%	0.0	0.0	
Rehabilitation & Physical Medicine	5	0	0	0	0.0%	0.0	0.0	
Hospice	5	0	0	0	0.0%	0.0	0.0	
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0	
Other Acute	5	0	0	0	0.0%	0.0	0.0	
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0	
Obstetrics	1	4	142	251	17.2%	0.7	1.8	
Psychiatric	5	0	0	0	0.0%	0.0	0.0	
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0	
ICU/CCU								
Medical-Surgical Intensive Care	1	3	76	383	35.0%	1.0	5.0	
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0	
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0	
Burn Care	5	0	0	0	0.0%	0.0	0.0	
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0	
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0	
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0	
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0	
Subacute care	5	0	0	0	0.0%	0.0	0.0	
Other inpatient	5	0	0	0	0.0%	0.0	0.0	

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	4	0	4.0	Surgical Personnel	5	0	5.0
Physicians & Dentists	12	6	15.0	Radiological Services Personnel	11	0	11.0
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	3	0	3.0
Dental Hygienists	0	0	0.0	Occupational Therapists	4	0	4.0
Registered Nurses	60	10	65.5	Occupational Therapy Assistants/Aides	1	0	1.0
Certified Nurse Midwives	1	0	1.0	Physical Therapists	7	0	7.0
Licensed Practical Nurses	7	0	7.0	Physical Therapy Assistants/Aides	2	1	2.2
Ancillary Nursing Personnel	10	1	10.5	Recreational Therapists	0	0	0.0
Physician Assistants	2	3	3.3	Dietitians & Nutritionists	3	0	3.0
Nurse Practitioners	7	1	7.5	Psychologists	0	0	0.0
Certified Registered Nurse Anesthetists	3	0	3.0	Social Workers	1	0	1.0
Clinical Nurse Specialists	1	0	1.0	All Other Health Professionals	15	0	15.0
Health Info Mgmt-Administrators/Technicians	9	1	9.5	All Other Personnel	123	24	135.5
Pharmacy Personnel	8	2	9.0				
Clinical Laboratory Personnel	14	0	14.0		Total 336	55	364.0

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

## 120 The Richland Hospital Inc

Richland Center, WI 53581	Richland Center, WI 53581		All GMS Hos	spitals	Analysis Are	ea	Volume G	roup	FY 2023 vs	FY 2023 vs. 2022	
Selected Financial Statistics		FY 2023	Value	Ratio	1 Value	Ratio	4 Value	Ratio	FY 2022	Ratio	
Gross Revenue as % of Total (	Gross Patient Revenue										
Medicare	\$79,662,008	51.3%	48.2%	1.06	43.0%	1.19	47.9%	1.07	52.7%	0.97	
Medical Assistance	\$24,326,561	15.7%	14.2%	1.10	12.2%	1.29	13.8%	1.13	16.1%	0.97	
Commercial	\$48,564,709	31.3%	32.4%	0.97	35.7%	0.88	33.5%	0.93	29.6%	1.05	
All Other	\$2,780,058	1.8%	5.2%	0.34	9.2%	0.19	4.8%	0.38	1.5%	1.20	
Deductions as % of Total Gros											
Medicare	\$46,474,382	29.9%	37.1%	0.81	33.3%	0.90	33.7%	0.89	28.7%	1.04	
Medical Assistance	\$17,461,042	11.2%	11.2%	1.00	9.7%	1.16	10.5%	1.07	11.8%	0.95	
Commercial	\$18,300,361	11.8%	14.9%	0.79	17.9%	0.66	14.1%	0.84	11.0%	1.07	
Charity Care	\$1,009,752	0.7%	0.7%	0.89	0.6%	1.05	0.6%	1.06	0.3%	2.56	
Bad Debt	\$2,266,495	1.5%	0.8%	1.72	0.9%	1.59	1.0%	1.41	1.6%	0.92	
All Other	\$239,437	0.2%	3.1%	0.05	5.1%	0.03	2.9%	0.05	0.0%	6.87	
Total Deductions	\$85,751,467	55.2%	67.9%	0.81	67.5%	0.82	62.8%	0.88	53.4%	1.03	
Other Revenue & Net Gains or	Losses										
Other Revenue as % of Total	Revenue	2.0%	6.4%	0.31	3.6%	0.54	6.2%	0.31	4.5%	0.44	
Net Gains/Losses as % of Ne	et Income	N/A	11.1%	N/A	53.3%	N/A	28.7%	N/A	N/A	N/A	
Expenses as % of Total Expen	ses										
Salary/Fringe Benefits	\$41,200,766	57.6%	41.6%	1.39	45.0%	1.28	47.2%	1.22	59.5%	0.97	
Supplies & Services	\$26,884,809	37.6%	52.7%	0.71	48.7%	0.77	46.1%	0.81	35.1%	1.07	
Capital Component	\$3,428,091	4.8%	5.7%	0.83	6.4%	0.75	6.7%	0.72	5.4%	0.90	
Fiscal Statistics											
Operating Margin (%)		-0.8%	6.4%	N/A	3.7%	N/A	6.7%	N/A	4.9%	N/A	
Total Hospital Net Income (%	o)	-0.5%	7.1%	N/A	7.7%	N/A	9.1%	N/A	2.2%	N/A	
Return on Equity (%)		-0.4%	3.1%	N/A	3.8%	N/A	4.6%	N/A	1.6%	N/A	
Current Ratio		5.7	2.9	1.98	3.0	1.88	14.3	0.40	7.3	0.78	
Days in Net Patient Accounts	Receivable	62.2	85.9	0.72	65.9	0.94	49.3	1.26	64.1	0.97	
Average Payment Period		42.0	125.5	0.33	98.2	0.43	35.0	1.20	34.8	1.21	
Equity Financing (%)		87.5%	57.8%	1.51	50.5%	1.73	57.4%	1.52	91.1%	0.96	
Long-Term Debt to Equity Ra	atio	0.0	0.4	0.10	0.4	0.09	0.1	0.30	0.0	1.94	
Times Interest Earned		0.0	12.0	N/A	9.1	N/A	16.7	N/A	0.0	N/A	
Total Asset Turnover		0.8	0.4	1.77	0.5	1.58	0.5	1.53	0.7	1.01	
Average Age of Plant (Years)	)	15.7	19.6	0.80	15.8	0.99	11.3	1.39	16.4	0.96	
Increase (Decrease) Total No		7.5%	3.9%	1.90	7.9%	0.94	3.0%	2.52	5.8%	1.28	
Outpatient Gross Revenue (9	% of Total GPR)	88.0%	67.6%	1.30	64.7%	1.36	82.2%	1.07	82.6%	1.07	
Net Revenue Statistics											
Inpatient Net Revenue per D	ischarge	\$7,275	\$19,469	0.37	\$21,761	0.33	\$12,086	0.60	\$12,328	0.59	
Inpatient Net Revenue per D	ay	\$1,956	\$3,859	0.51	\$4,214	0.46	\$3,093	0.63	\$2,935	0.67	
Outpatient Net Revenue per	Visit	\$1,064	\$875	1.22	\$819	1.30	\$740	1.44	\$931	1.14	
Income State	ment	:	As	sets		-	Liabili	ties & Fun	d Balances		
Gross Patient Revenue (GPR)	\$155,333,336	Cash & Ca	sh Equivalents		\$28,767,144	Curre	nt Liabilities		\$7	7,854,579	
Less Deductions	\$85,751,467		t Receivables		\$11,853,719	: Long-	Term Debt			3,162,300	
Net Patient Revenue	\$69,581,869	Other Rece			\$557,515	, 0	Liabilities			\$711,200	
Plus Other Revenue	\$1,388,444				,	Sub				1,728,079	
Total Revenue	\$70,970,312	Land, Build	lings & Equipmer	nt (Net)	\$23,953,862				7	, ,,,,,,	
Less Expenses	\$71,513,666	Other Asse		` /	\$28,865,906	Unres	tricted Fund Ba	lance	\$82	2,270,066	
	Ţ,cc,500				, -,,	Restricted Fund Balance			70-		
Non-Operating Gains/Losses	\$166,553					: Restri	cted Fund Bala	nce		\$79,852	

### 121 SSM Health Ripon Community Hospital

845 Parkside Street Ripon, WI 54971 920-748-3101 Fiscal Year: 01/01 to 12/31

Type: GMS

Control:

Critical Access Hospital Religious Organization County: Fond du Lac

Analysis Area: Lake Winnebago (3)

Volume Group: 2

		All GMS Ho	spitals	Analysis	Area	Volume Group		FY 2023 vs.	2022
				3		2			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	30.8%	61.5%	0.50	60.2%	0.51	19.5%	1.58	31.2%	0.99
Obstetrics	0.0%	41.1%	N/A	34.1%	N/A	12.6%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	39.5%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	30.8%	61.6%	0.50	57.4%	0.54	19.6%	1.57	31.2%	0.99
Average Census (Patients)									
Adult Medical-Surgical	4.9	24.9	0.20	23.5	0.21	2.6	1.90	4.1	1.21
Obstetrics	0.0	5.0	N/A	4.7	N/A	0.5	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	0.5	N/A	0.0	N/A	0.0	N/A
Total Hospital	4.9	44.9	0.11	34.4	0.14	2.9	1.71	4.1	1.21
Average Length of Stay (Days)									
Adult Medical-Surgical	4.1	4.5	0.89	4.0	1.01	3.6	1.12	4.3	0.95
Obstetrics	0.0	2.4	N/A	2.4	N/A	1.8	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	3.3	N/A	0.0	N/A	0.0	N/A
Total Hospital	4.1	4.9	0.84	4.2	0.97	3.2	1.26	4.4	0.92
Surgical Operations									
Inpatient	63	989	0.06	966	0.07	169	0.37	80	0.79
Outpatient	428	4,208	0.10	5,983	0.07	1,744	0.25	571	0.75
Inpatient as % of All Surgeries	12.8%	19.0%	0.67	13.9%	0.92	8.9%	1.45	12.3%	1.04
Outpatient Visits									
Non-Emergency Visits	13,291	131,799	0.10	87,094	0.15	28,500	0.47	22,455	0.59
Emergency Visits	9,628	16,822	0.57	15,140	0.64	5,439	1.77	9,520	1.01
Full-Time Equivalents (FTEs)									
Administrators	1.0	17.5	0.06	11.2	0.09	5.9	0.17	1.0	1.00
Nurses, Licensed	41.7	232.9	0.18	165.8	0.25	39.4	1.06	33.3	1.25
Ancillary Nursing Personnel	0.0	42.6	N/A	14.8	N/A	6.0	N/A	0.0	N/A
All Other Personnel	83.7	453.0	0.18	252.7	0.33	78.1	1.07	74.2	1.13
Total FTEs	126.3	746.0	0.17	444.5	0.28	129.4	0.98	108.4	1.17
FTEs per 100 Patient Census (Adjusted)									
Administrators	3.5	12.3	0.29	9.5	0.37	29.9	0.12	3.1	1.13
Nurses, Licensed	146.3	163.8	0.89	140.0	1.04	199.9	0.73	103.4	1.42
Ancillary Nursing Personnel	0.0	30.0	N/A	12.5	N/A	30.4	N/A	0.0	N/A
All Other Personnel	293.7	318.6	0.92	213.4	1.38	396.6	0.74	230.6	1.27
Total FTEs	443.5	524.6	0.85	375.4	1.18	656.8	0.68	337.1	1.32
Total Hospital:	Contract with:		Modi	care-certified Sv	vina Bods		Newborn	Nursary:	

Total Hospital:

Beds Set Up & Staffed 16

Discharges 442

Inpatient Days 1,798

Contract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

Yes Yes Medicare-certified Swing Beds: Average Beds Used Discharges Inpatient Days

Newborn Nursery:
1 Bassinets
4 Total Births
387 Newborn Days

0

0

0

## 121 SSM Health Ripon Community Hospital

Ripon, WI 54971

Tupon, o.o.	Level of	Beds Set Up & Staffed	Discharges &	Patient Days	Occupancy	Average Census	Average Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical					, ,	,	, <u>, , , , , , , , , , , , , , , , , , </u>
Adult Medical-Surgical, Acute	1	16	442	1,798	30.8%	4.9	4.1
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	3	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	1	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0
Burn Care	3	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	3	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	1	0	1.0	Surgical Personnel		0	2	1.2
Physicians & Dentists	4	3	6.3	Radiological Services Personnel		2	10	10.0
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		1	1	1.9
Dental Hygienists	0	0	0.0	Occupational Therapists		0	1	0.6
Registered Nurses	17	37	38.0	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		3	2	4.5
Licensed Practical Nurses	0	1	0.7	Physical Therapy Assistants/Aides		0	0	0.0
Ancillary Nursing Personnel	0	0	0.0	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	1	0	1.0	Psychologists		0	1	0.7
Certified Registered Nurse Anesthetists	2	1	2.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		10	26	24.3
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		16	31	31.0
Pharmacy Personnel	0	3	1.7					
Clinical Laboratory Personnel	0	0	0.0		Total	57	121	126.3

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

## 121 SSM Health Ripon Community Hospital

Ripon, WI 54971			All GMS Hos	spitals	Analysis Are	ea	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	3 Value	Ratio	2 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total Gr	oss Patient Revenue									
Medicare	\$42,202,981	53.8%	48.2%	1.12	49.9%	1.08	47.8%	1.13	53.2%	1.01
Medical Assistance	\$7,435,126	9.5%	14.2%	0.67	11.2%	0.84	12.9%	0.74	9.5%	1.00
Commercial	\$26,717,369	34.1%	32.4%	1.05	35.7%	0.95	35.2%	0.97	34.5%	0.99
All Other	\$2,034,117	2.6%	5.2%	0.50	3.1%	0.82	4.2%	0.62	2.9%	0.91
Deductions as % of Total Gross										
Medicare	\$28,192,516	36.0%	37.1%	0.97	36.8%	0.98	28.9%	1.24	31.9%	1.13
Medical Assistance	\$5,997,094	7.7%	11.2%	0.68	8.8%	0.87	8.0%	0.95	8.5%	0.90
Commercial	\$11,243,462	14.3%	14.9%	0.96	16.3%	0.88	13.7%	1.05	12.6%	1.14
Charity Care	\$1,259,906	1.6%	0.7%	2.20	0.8%	2.07	0.6%	2.84	0.4%	3.81
Bad Debt	-\$1,171,333	-1.5%	0.8%	N/A	0.7%	N/A	0.8%	N/A	2.9%	N/A
All Other	\$1,107,722	1.4%	3.1%	0.45	1.8%	0.79	5.2%	0.27	1.7%	0.83
Total Deductions	\$46,629,367	59.5%	67.9%	0.88	65.2%	0.91	57.3%	1.04	58.0%	1.02
Other Revenue & Net Gains or L	.osses									
Other Revenue as % of Total F	Revenue	2.8%	6.4%	0.44	2.4%	1.16	2.9%	0.96	0.7%	4.04
Net Gains/Losses as % of Net	Income	N/A	11.1%	N/A	16.2%	N/A	7.9%	N/A	N/A	N/A
Expenses as % of Total Expense	es .									
Salary/Fringe Benefits	\$16,547,069	49.7%	41.6%	1.20	38.2%	1.30	41.9%	1.19	41.1%	1.21
Supplies & Services	\$14,507,024	43.6%	52.7%	0.83	56.2%	0.78	51.7%	0.84	46.6%	0.94
Capital Component	\$2,207,474	6.6%	5.7%	1.16	5.6%	1.18	6.4%	1.03	12.3%	0.54
Fiscal Statistics										
Operating Margin (%)		-1.8%	6.4%	N/A	11.1%	N/A	12.9%	N/A	0.3%	N/A
Total Hospital Net Income (%)		-1.7%	7.1%	N/A	13.0%	N/A	13.9%	N/A	0.3%	N/A
Return on Equity (%)		-1.6%	3.1%	N/A	9.2%	N/A	1.2%	N/A	0.2%	N/A
Current Ratio		9.4	2.9	3.27	27.3	0.34	1.0	9.45	31.2	0.30
Days in Net Patient Accounts F	Receivable	74.2	85.9	0.86	50.2	1.48	442.3	0.17	52.8	1.41
Average Payment Period		15.4	125.5	0.12	13.9	1.10	1183.6	0.01	12.7	1.22
Equity Financing (%)		58.6%	57.8%	1.01	94.3%	0.62	33.2%	1.76	37.3%	1.57
Long-Term Debt to Equity Ration	0	0.0	0.4	N/A	0.0	N/A	1.2	N/A	1.6	N/A
Times Interest Earned		0.0	12.0	N/A	761.1	N/A	46.5	N/A	1.1	N/A
Total Asset Turnover		0.9	0.4	2.17	0.7	1.33	0.1	11.08	0.6	1.58
Average Age of Plant (Years)		8.1	19.6	0.41	8.8	0.92	99.6	0.08	5.2	1.57
Increase (Decrease) Total Net	Patient Revenue	-3.8%	3.9%	N/A	5.6%	N/A	20.1%	N/A	2.7%	N/A
Outpatient Gross Revenue (%	of Total GPR)	83.9%	67.6%	1.24	71.7%	1.17	85.5%	0.98	86.5%	0.97
Net Revenue Statistics										
Inpatient Net Revenue per Dis	charge	\$15,017	\$19,469	0.77	\$13,116	1.14	\$16,973	0.88	\$17,448	0.86
Inpatient Net Revenue per Day	1	\$3,727	\$3,859	0.97	\$3,156	1.18	\$3,576	1.04	\$3,087	1.21
Outpatient Net Revenue per Vi	sit	\$1,042	\$875	1.19	\$911	1.14	\$948	1.10	\$920	1.13
Income Statem	ent		As	sets		:	Liabili	ties & Fund	d Balances	
Gross Patient Revenue (GPR)	\$78,389,593	Cash & Ca	sh Equivalents		\$300	Curre	nt Liabilities			,321,756
Less Deductions	\$46,629,367		Receivables		\$6,455,200	: Long-	Term Debt			\$0
Net Patient Revenue	\$31,760,226	Other Rece			\$465,604	,	Liabilities		\$13	3,278,886
Plus Other Revenue	\$925,457				,,		total			,600,642
Total Revenue	\$32,685,684	Land, Build	lings & Equipmer	nt (Net)	\$21,435,326					, ,
Less Expenses	\$33,261,566	Other Asse	•	( )	\$6,933,068	Unres	tricted Fund Ba	lance	\$20	,688,856
Non-Operating Gains/Losses	\$13,089				, -,,		cted Fund Bala		7_0	\$0
										ΨU

## 122 River Falls Area Hospital

1629 East Division Street River Falls, WI 54022

715-425-6155

Fiscal Year: Type:

Control:

01/01 to 12/31

Other Not-For-Profit

GMS

Critical Access Hospital

County: Analysis Area:

Saint Croix West Central (5A)

Volume Group:

		All GMS Ho	espitals	Analysis 5A	Area	Volume G	roup	FY 2023 vs	s. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	16.4%	61.5%	0.27	56.8%	0.29	32.8%	0.50	21.6%	0.76
Obstetrics	0.0%	41.1%	N/A	34.7%	N/A	18.9%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	16.4%	61.6%	0.27	54.3%	0.30	35.7%	0.46	21.6%	0.76
Average Census (Patients)									
Adult Medical-Surgical	2.9	24.9	0.12	12.6	0.23	5.6	0.53	3.9	0.76
Obstetrics	0.0	5.0	N/A	2.6	N/A	8.0	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	2.9	44.9	0.07	18.5	0.16	8.1	0.37	3.9	0.76
Average Length of Stay (Days)									
Adult Medical-Surgical	2.3	4.5	0.50	4.3	0.53	3.8	0.60	2.6	0.86
Obstetrics	0.0	2.4	N/A	2.3	N/A	2.1	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	2.3	4.9	0.47	4.4	0.51	3.8	0.60	2.6	0.86
Surgical Operations									
Inpatient	101	989	0.10	358	0.28	135	0.75	95	1.06
Outpatient	1,419	4,208	0.34	2,715	0.52	1,616	0.88	1,518	0.93
Inpatient as % of All Surgeries	6.6%	19.0%	0.35	11.6%	0.57	7.7%	0.86	5.9%	1.13
Outpatient Visits									
Non-Emergency Visits	13,751	131,799	0.10	80,185	0.17	55,406	0.25	12,735	1.08
Emergency Visits	7,111	16,822	0.42	8,854	0.80	8,784	0.81	6,146	1.16
Full-Time Equivalents (FTEs)									
Administrators	12.3	17.5	0.71	10.4	1.19	10.8	1.14	16.7	0.74
Nurses, Licensed	52.3	232.9	0.22	132.4	0.39	65.3	0.80	44.1	1.18
Ancillary Nursing Personnel	3.5	42.6	0.08	20.9	0.17	8.4	0.41	4.0	0.87
All Other Personnel	54.1	453.0	0.12	273.9	0.20	151.7	0.36	56.6	0.96
Total FTEs	122.2	746.0	0.16	437.6	0.28	236.3	0.52	121.4	1.01
FTEs per 100 Patient Census (Adjusted)									
Administrators	48.7	12.3	3.96	13.2	3.70	21.5	2.27	50.8	0.96
Nurses, Licensed	206.4	163.8	1.26	167.9	1.23	129.7	1.59	133.8	1.54
Ancillary Nursing Personnel	13.8	30.0	0.46	26.5	0.52	16.8	0.82	12.1	1.13
All Other Personnel	213.7	318.6	0.67	347.5	0.62	301.4	0.71	171.7	1.25
Total FTEs	482.7	524.6	0.92	555.1	0.87	469.3	1.03	368.5	1.31
Total Hospital:	Contract with:		Medicare-certified Swing Beds: Newborn Nurser				Nursery:		
Beds Set Up & Staffed 18	Health Maintenance			verage Beds Us		4		ssinets 0	
D: 1 175	0 : " (11140	Yes	_	~		7.4		n	•

Discharges 475 Inpatient Days 1,076

Organization (HMO) Preferred Provider Organization (PPO)

Yes Yes Discharges Inpatient Days

71 Total Births 888 Newborn Days

0 0

### 122 River Falls Area Hospital

River Falls, WI 54022

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	18	475	1,076	16.4%	2.9	2.3
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	5	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	3	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	11	2	12.3	Surgical Personnel		2	3	4.4
Physicians & Dentists	0	2	1.0	Radiological Services Personnel		0	3	2.3
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		1	2	2.2
Dental Hygienists	0	0	0.0	Occupational Therapists		0	2	1.2
Registered Nurses	9	61	51.3	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		5	2	6.4
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		0	1	8.0
Ancillary Nursing Personnel	0	9	3.5	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	1	0.8
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	1	0	1.0	All Other Health Professionals		1	8	7.0
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		8	17	16.7
Pharmacy Personnel	1	5	4.4					
Clinical Laboratory Personnel	0	0	0.0		Total	42	123	122.2

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

### 122 River Falls Area Hospital

River Falls, WI 54022			All GMS Hos	spitals	Analysis Are	ea	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	5A Value	Ratio	3 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$42,213,840	52.8%	48.2%	1.10	51.7%	1.02	50.4%	1.05	53.3%	0.99
Medical Assistance	\$6,380,929	8.0%	14.2%	0.56	12.2%	0.65	11.9%	0.67	9.2%	0.86
Commercial	\$30,252,510	37.8%	32.4%	1.17	31.5%	1.20	34.9%	1.08	35.9%	1.05
All Other	\$1,144,489	1.4%	5.2%	0.27	4.7%	0.31	2.7%	0.52	1.5%	0.93
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$21,621,022	27.0%	37.1%	0.73	34.8%	0.78	34.8%	0.78	25.7%	1.05
Medical Assistance	\$3,128,700	3.9%	11.2%	0.35	8.8%	0.44	8.4%	0.46	4.2%	0.92
Commercial	\$9,378,863	11.7%	14.9%	0.79	10.5%	1.12	13.4%	0.88	11.2%	1.05
Charity Care	\$305,423	0.4%	0.7%	0.52	0.4%	1.01	0.7%	0.55	0.3%	1.10
Bad Debt	\$956,643	1.2%	0.8%	1.41	1.1%	1.05	1.0%	1.25	1.7%	0.69
All Other	\$1,240,111	1.6%	3.1%	0.50	3.0%	0.51	1.9%	0.84	1.7%	0.91
Total Deductions	\$36,630,763	45.8%	67.9%	0.67	58.7%	0.78	60.1%	0.76	44.9%	1.02
Other Revenue & Net Gains of										
Other Revenue as % of Tota		3.3%	6.4%	0.52	4.2%	0.80	3.7%	0.91	4.3%	0.77
Net Gains/Losses as % of N	let Income	N/A	11.1%	N/A	33.8%	N/A	21.8%	N/A	N/A	N/A
Expenses as % of Total Expe	nses									
Salary/Fringe Benefits	\$17,299,179	42.3%	41.6%	1.02	48.8%	0.87	46.1%	0.92	40.8%	1.04
Supplies & Services	\$20,336,619	49.7%	52.7%	0.94	46.5%	1.07	46.6%	1.07	50.5%	0.98
Capital Component	\$3,247,632	7.9%	5.7%	1.38	4.7%	1.69	7.3%	1.09	8.6%	0.92
Fiscal Statistics										
Operating Margin (%)		8.9%	6.4%	1.39	4.9%	1.82	8.5%	1.04	7.5%	1.18
Total Hospital Net Income (	%)	8.8%	7.1%	1.24	7.2%	1.22	10.7%	0.82	7.4%	1.19
Return on Equity (%)	,	21.6%	3.1%	7.07	1.3%	16.57	2.9%	7.51	17.3%	1.25
Current Ratio		1.5	2.9	0.52	1.1	1.32	1.7	0.87	1.6	0.91
Days in Net Patient Account	ts Receivable	55.0	85.9	0.64	210.1	0.26	136.5	0.40	52.7	1.04
Average Payment Period		50.3	125.5	0.40	460.7	0.11	286.0	0.18	42.9	1.17
Equity Financing (%)		657.0%	57.8%	11.37	38.6%	17.02	49.5%	13.26	615.7%	1.07
Long-Term Debt to Equity R	atio	0.0	0.4	0.00	0.9	0.00	0.6	0.00	0.0	1.01
Times Interest Earned		6.9	12.0	0.57	22.9	0.30	15.7	0.44	4.9	1.40
Total Asset Turnover		2.5	0.4	5.77	0.2	13.91	0.3	9.35	2.3	1.05
Average Age of Plant (Years	3)	13.4	19.6	0.68	56.0	0.24	26.1	0.51	12.0	1.11
Increase (Decrease) Total N		3.1%	3.9%	0.77	7.4%	0.41	9.7%	0.31	1.2%	2.65
Outpatient Gross Revenue		88.4%	67.6%	1.31	76.6%	1.15	84.3%	1.05	88.2%	1.00
Net Revenue Statistics	(20.00.10.00.00.00)									
Inpatient Net Revenue per I	Discharge	\$12,275	\$19,469	0.63	\$17,024	0.72	\$14,823	0.83	\$10,520	1.17
Inpatient Net Revenue per I		\$2,804	\$3,859	0.73	\$3,633	0.77	\$3,524	0.80	\$3,041	0.92
Outpatient Net Revenue per	<u> </u>	\$1,777	\$875	2.03	\$979	1.81	\$832	2.13	\$1,945	0.91
Income Stat			•	sets	Ψ0.0	;			d Balances	
Gross Patient Revenue (GPR)	\$79,991,769	Cash & Ca	sh Equivalents	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	\$216,169	Curre	nt Liabilities			5,286,887
Less Deductions	\$36,630,763		Receivables		\$6,537,154	•	Term Debt		4.5	\$46,759
Net Patient Revenue	\$43,361,006	Other Rece			\$89,168		Liabilities		-\$106	5,695,902
Plus Other Revenue	\$1,498,618	:			ψου, ιου		total			,362,256
Total Revenue	\$44,859,624	Land Build	lings & Equipmer	nt (Net)	\$10,324,005		10.		Ψίσι	,502,200
Less Expenses	\$40,883,430	Other Asse		( )	\$1,032,265	Unres	stricted Fund Ba	lance	<u>\$</u> 110	,561,016
Non-Operating Gains/Losses	-\$39,962	31.017.000	·- <del>-</del>		ψ.,002,200		icted Fund Bala		ψΠο	\$0
Net Income	\$3,936,232	Total Asset	s		\$18,198,761		Liabilities & Fun		\$18	3,198,761
1407 IIIOOIIIO	Ψ0,000,202	Total Asset	.0		Ψ10,100,701	Total	LIADIIIIIOS & I UII	d Dalai loc	ψια	,, 100,101

#### 123 ThedaCare Medical Center - Shawano

100 County Road B Shawano, WI 54166 715-526-2111

Fiscal Year: 01/01 to 12/31

Control:

Type: GMS

Critical Access Hospital Other Not-For-Profit

County: Shawano

Analysis Area: Northeastern (4)

Volume Group:

		All GMS Ho	ospitals	Analysis A	Area	Volume G 5	roup	FY 2023 vs.	. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)	112020	Value	ratio	value	ratio	value	ratio	1 1 2022	ratio
Adult Medical-Surgical	49.8%	61.5%	0.81	54.9%	0.91	54.8%	0.91	59.6%	0.84
Obstetrics	28.4%	41.1%	0.69	36.7%	0.03	34.5%	0.82	31.6%	0.90
Pediatrics	0.0%	67.0%	N/A	19.4%	0.05 N/A	0.0%	0.02 N/A	0.0%	N/A
Total Hospital	46.9%	61.6%	0.76	53.2%	0.88	59.6%	0.79	55.0%	0.85
Average Census (Patients)	40.970	01.070	0.70			39.070	0.79	33.0 /0	0.00
Adult Medical-Surgical	9.5	24.9	0.38	24.8	0.38	15.8	0.60	10.7	0.88
Obstetrics	1.1	5.0	0.23	4.3	0.26	2.9	0.39	1.3	0.90
Pediatrics	0.0	1.7	N/A	0.4	N/A	0.0	N/A	0.0	N/A
Total Hospital	10.8	44.9	0.24	44.4	0.24	29.6	0.36	12.1	0.89
Average Length of Stay (Days)			<del></del>					<del></del>	
Adult Medical-Surgical	3.3	4.5	0.73	4.0	0.82	4.2	0.80	3.5	0.95
Obstetrics	2.2	2.4	0.91	2.4	0.91	2.3	0.95	2.1	1.03
Pediatrics	0.0	3.8	N/A	2.9	N/A	0.0	N/A	0.0	N/A
Total Hospital	3.1	4.9	0.64	4.3	0.73	4.4	0.71	3.3	0.95
Surgical Operations			9.9.1						
Inpatient	175	989	0.18	829	0.21	409	0.43	255	0.69
Outpatient	2,786	4,208	0.66	6,019	0.46	2,735	1.02	2,915	0.96
Inpatient as % of All Surgeries	5.9%	19.0%	0.31	12.1%	0.49	13.0%	0.45	8.0%	0.73
Outpatient Visits			9. 9						
Non-Emergency Visits	75,736	131,799	0.57	197,548	0.38	92,528	0.82	77,650	0.98
Emergency Visits	20,892	16,822	1.24	18,660	1.12	17,976	1.16	20,561	1.02
Full-Time Equivalents (FTEs)									
Administrators	6.0	17.5	0.34	19.4	0.31	12.7	0.47	8.0	0.75
Nurses, Licensed	73.8	232.9	0.32	276.2	0.27	137.2	0.54	78.7	0.94
Ancillary Nursing Personnel	0.6	42.6	0.01	44.0	0.01	29.9	0.02	7.5	0.08
All Other Personnel	164.8	453.0	0.36	479.5	0.34	239.1	0.69	166.3	0.99
Total FTEs	245.2	746.0	0.33	819.1	0.30	418.9	0.59	260.5	0.94
FTEs per 100 Patient Census (Adjusted)									
Administrators	6.6	12.3	0.53	10.2	0.65	10.9	0.60	8.6	0.77
Nurses, Licensed	80.8	163.8	0.49	144.4	0.56	117.7	0.69	84.4	0.96
Ancillary Nursing Personnel	0.7	30.0	0.02	23.0	0.03	25.6	0.03	8.1	0.08
All Other Personnel	180.5	318.6	0.57	250.7	0.72	205.0	0.88	178.5	1.01
Total FTEs	268.6	524.6	0.51	428.2	0.63	359.2	0.75	279.6	0.96
Total Hospital:	Contract with:			care-certified Sv	wing Beds:		Newborn	rn Nursery:	

Beds Set Up & Staffed 23 Discharges 1,260 Inpatient Days 3,935

Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

Yes Yes Average Beds Used Discharges Inpatient Days

1 Bassinets 7 **Total Births** 206 46 Newborn Days 392

7

### 123 ThedaCare Medical Center - Shawano

Shawano, WI 54166

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	19	1,036	3,455	49.8%	9.5	3.3
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	2	0	31	65	0.0%	0.2	2.1
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	4	189	415	28.4%	1.1	2.2
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	2	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	6	0	6.0	Surgical Personnel		4	0	4.0
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		14	6	15.3
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		3	6	5.2
Dental Hygienists	0	0	0.0	Occupational Therapists		2	0	2.0
Registered Nurses	56	37	72.8	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		4	1	4.7
Licensed Practical Nurses	1	0	1.0	Physical Therapy Assistants/Aides		3	0	3.0
Ancillary Nursing Personnel	0	2	0.6	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		49	18	55.9
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		50	20	60.2
Pharmacy Personnel	8	0	8.0					
Clinical Laboratory Personnel	6	1	6.6		Total	206	91	245.2

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 123 ThedaCare Medical Center - Shawano

Shawano, WI 54166	Cilawano		All GMS Hos	spitals	Analysis Are	a	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	4 Value	Ratio	5 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$88,494,205	37.5%	48.2%	0.78	48.2%	0.78	51.3%	0.73	39.2%	0.95
Medical Assistance	\$34,566,505	14.6%	14.2%	1.03	12.5%	1.17	15.3%	0.95	14.7%	0.99
Commercial	\$109,225,188	46.2%	32.4%	1.43	33.9%	1.37	29.5%	1.57	44.6%	1.04
All Other	\$4,011,313	1.7%	5.2%	0.32	5.4%	0.31	3.8%	0.45	1.4%	1.20
Deductions as % of Total Gro	oss Patient Revenue									
Medicare	\$71,031,679	30.1%	37.1%	0.81	37.4%	0.80	39.7%	0.76	32.1%	0.94
Medical Assistance	\$31,355,381	13.3%	11.2%	1.19	10.1%	1.31	12.1%	1.10	13.2%	1.01
Commercial	\$34,443,879	14.6%	14.9%	0.98	15.8%	0.92	13.1%	1.11	12.4%	1.18
Charity Care	\$1,608,823	0.7%	0.7%	0.93	0.5%	1.28	0.8%	0.83	0.7%	1.02
Bad Debt	\$5,487,374	2.3%	0.8%	2.74	0.8%	2.98	1.2%	1.96	1.3%	1.82
All Other	\$1,264,957	0.5%	3.1%	0.17	3.5%	0.15	2.2%	0.24	0.4%	1.36
Total Deductions	\$145,192,093	61.4%	67.9%	0.91	68.2%	0.90	69.2%	0.89	60.0%	1.02
Other Revenue & Net Gains	or Losses									
Other Revenue as % of Tot	al Revenue	1.2%	6.4%	0.19	3.6%	0.33	3.8%	0.32	5.1%	0.24
Net Gains/Losses as % of N	Net Income	N/A	11.1%	N/A	14.6%	N/A	15.2%	N/A	0.0%	N/A
Expenses as % of Total Expe	enses									
Salary/Fringe Benefits	\$40,568,864	50.2%	41.6%	1.21	43.1%	1.17	40.1%	1.25	52.3%	0.96
Supplies & Services	\$35,295,747	43.7%	52.7%	0.83	50.8%	0.86	54.4%	0.80	41.6%	1.05
Capital Component	\$4,880,932	6.0%	5.7%	1.05	6.2%	0.98	5.5%	1.10	6.1%	1.00
Fiscal Statistics	•••••••••••••••									
Operating Margin (%)		12.4%	6.4%	1.95	10.1%	1.23	5.0%	2.50	14.9%	0.83
Total Hospital Net Income (	%)	12.4%	7.1%	1.75	11.6%	1.07	5.8%	2.14	14.9%	0.83
Return on Equity (%)	•	11.3%	3.1%	3.69	7.9%	1.43	2.3%	4.88	15.4%	0.73
Current Ratio		46.0	2.9	16.01	6.2	7.45	2.8	16.42	-82.3	N/A
Days in Net Patient Accoun	ts Receivable	52.1	85.9	0.61	54.4	0.96	86.5	0.60	45.9	1.13
Average Payment Period		5.7	125.5	0.05	44.2	0.13	128.9	0.04	-2.3	N/A
Equity Financing (%)		95.9%	57.8%	1.66	79.9%	1.20	62.5%	1.53	97.1%	0.99
Long-Term Debt to Equity F	Ratio	0.0	0.4	0.08	0.1	0.21	0.3	0.10	0.0	0.86
Times Interest Earned		0.0	12.0	N/A	18.0	N/A	12.9	N/A	0.0	N/A
Total Asset Turnover		0.9	0.4	2.13	0.7	1.36	0.4	2.30	1.0	0.88
Average Age of Plant (Year	s)	7.0	19.6	0.36	11.5	0.61	21.5	0.33	6.3	1.12
Increase (Decrease) Total N		7.5%	3.9%	1.90	3.8%	1.98	0.2%	39.16	11.7%	0.64
Outpatient Gross Revenue	(% of Total GPR)	88.2%	67.6%	1.31	75.5%	1.17	74.2%	1.19	87.0%	1.01
Net Revenue Statistics										
Inpatient Net Revenue per l	Discharge	\$5,834	\$19,469	0.30	\$14,714	0.40	\$12,524	0.47	\$5,867	0.99
Inpatient Net Revenue per l	Day	\$1,844	\$3,859	0.48	\$3,218	0.57	\$2,770	0.67	\$1,771	1.04
Outpatient Net Revenue pe	r Visit	\$923	\$875	1.06	\$732	1.26	\$766	1.21	\$810	1.14
Income State	tement	:	As	sets		:	Liabili	ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$236,297,210	Cash & Ca	sh Equivalents		\$39,414,283	Curre	nt Liabilities			1,199,887
Less Deductions	\$145,192,093		Receivables		\$12,999,808		Term Debt			2,979,923
Net Patient Revenue	\$91,105,117	Other Rece			\$0		· Liabilities		·	\$0
Plus Other Revenue	\$1,119,815				**		ototal		\$4	1,179,810
Total Revenue	\$92,224,930	: Land, Build	ings & Equipmer	nt (Net)	\$46,387,052	:				. ,- ,-
Less Expenses	\$80,745,543	Other Asse		` '	\$2,755,633	Unres	stricted Fund Ba	lance	\$97	7,376,965
Non-Operating Gains/Losses	-\$210	1			, ,		icted Fund Bala		70.	\$0
Net Income	\$11,479,177	Total Asset	S		\$101,556,776		Liabilities & Fun		\$101	1,556,775
	ψ,σ,		-		7.0.,000,110				Ψίσι	, , , , , , , , ,

## 124 Aurora Medical Center - Sheboygan County

3400 Union Ave Sheboygan, WI 53081 920-802-2100

Fiscal Year: 01/01 to 12/31

Type: GMS

Control:

General Medical & Surgical Other Not-For-Profit

County: Analysis Area:

Sheboygan Northeastern (4)

olume/	Group:
--------	--------

		All GMS Ho	spitals	Analysis	Area	Volume G	roup	FY 2023 vs.	2022
				4		7			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	63.3%	61.5%	1.03	54.9%	1.15	75.8%	0.84	71.2%	0.89
Obstetrics	38.5%	41.1%	0.94	36.7%	0.13	51.5%	0.75	36.3%	1.06
Pediatrics	0.0%	67.0%	N/A	19.4%	N/A	55.6%	N/A	0.0%	N/A
Total Hospital	56.7%	61.6%	0.92	53.2%	1.06	70.4%	0.81	56.7%	1.00
Average Census (Patients)									
Adult Medical-Surgical	36.7	24.9	1.47	24.8	1.48	100.5	0.37	37.0	0.99
Obstetrics	4.6	5.0	0.92	4.3	1.07	13.4	0.35	4.4	1.06
Pediatrics	0.0	1.7	N/A	0.4	N/A	4.8	N/A	0.0	N/A
Total Hospital	70.3	44.9	1.57	44.4	1.58	190.9	0.37	65.7	1.07
Average Length of Stay (Days)									
Adult Medical-Surgical	3.8	4.5	0.84	4.0	0.94	4.8	0.79	4.5	0.84
Obstetrics	1.9	2.4	0.80	2.4	0.81	2.5	0.78	1.9	1.03
Pediatrics	0.0	3.8	N/A	2.9	N/A	4.2	N/A	0.0	N/A
Total Hospital	4.2	4.9	0.87	4.3	0.99	5.2	0.81	4.6	0.91
Surgical Operations									
Inpatient	829	989	0.84	829	1.00	3,644	0.23	685	1.21
Outpatient	5,705	4,208	1.36	6,019	0.95	11,922	0.48	5,177	1.10
Inpatient as % of All Surgeries	12.7%	19.0%	0.67	12.1%	1.05	23.4%	0.54	11.7%	1.09
Outpatient Visits									
Non-Emergency Visits	90,121	131,799	0.68	197,548	0.46	419,931	0.21	85,119	1.06
Emergency Visits	27,734	16,822	1.65	18,660	1.49	42,605	0.65	25,070	1.11
Full-Time Equivalents (FTEs)									
Administrators	11.9	17.5	0.68	19.4	0.61	59.1	0.20	10.8	1.10
Nurses, Licensed	322.2	232.9	1.38	276.2	1.17	886.0	0.36	294.3	1.09
Ancillary Nursing Personnel	103.0	42.6	2.42	44.0	2.34	175.9	0.59	87.8	1.17
All Other Personnel	508.7	453.0	1.12	479.5	1.06	1,728.4	0.29	488.7	1.04
Total FTEs	945.8	746.0	1.27	819.1	1.15	2,849.5	0.33	881.5	1.07
FTEs per 100 Patient Census (Adjusted)									
Administrators	4.8	12.3	0.39	10.2	0.47	11.2	0.43	4.2	1.14
Nurses, Licensed	129.4	163.8	0.79	144.4	0.90	167.8	0.77	114.0	1.14
Ancillary Nursing Personnel	41.4	30.0	1.38	23.0	1.80	33.3	1.24	34.0	1.22
All Other Personnel	204.4	318.6	0.64	250.7	0.82	327.4	0.62	189.2	1.08
Total FTEs	379.9	524.6	0.72	428.2	0.89	539.8	0.70	341.3	1.11
Total Hospital:	Contract with:		Modi	care-certified S	wing Rode:		Nowborn	Nursary:	

Total Hospital: Beds Set Up & Staffed 124 Discharges 6,090 Inpatient Days 25,659 Contract with: Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

Yes Yes **Medicare-certified Swing Beds: Newborn Nursery:** Average Beds Used 0 Bassinets 12 Discharges 0 839 Total Births Inpatient Days 0 Newborn Days 1,315

# **124 Aurora Medical Center - Sheboygan County** Sheboygan, WI 53081

70 /		Beds Set Up				Average	Average	
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay	
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)	
General Medical-Surgical								
Adult Medical-Surgical, Acute	1	58	3,526	13,408	63.3%	36.7	3.8	
Orthopedic	2	0	0	0	0.0%	0.0	0.0	
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0	
Hospice	2	0	0	0	0.0%	0.0	0.0	
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0	
Other Acute	3	0	0	0	0.0%	0.0	0.0	
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0	
Obstetrics	1	12	869	1,686	38.5%	4.6	1.9	
Psychiatric	1	28	1,015	5,777	56.5%	15.8	5.7	
Alcoholism/chemical dependency	2	0	0	0	0.0%	0.0	0.0	
ICU/CCU								
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0	
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0	
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0	
Burn Care	5	0	0	0	0.0%	0.0	0.0	
Mixed Intensive Care	1	11	545	2,983	74.3%	8.2	5.5	
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0	
Neonatal Intensive/Intermediate Care	1	10	89	977	26.8%	2.7	11.0	
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0	
Subacute care	5	0	0	0	0.0%	0.0	0.0	
Other inpatient	2	5	159	828	45.4%	2.3	5.2	

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Nu	mber	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full	l-Time	Part-Time	FTE
Administrators/Assistant Administrators	11	1	11.9	Surgical Personnel		20	11	27.1
Physicians & Dentists	43	16	46.5	Radiological Services Personnel		27	31	41.7
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		12	9	13.5
Dental Hygienists	0	0	0.0	Occupational Therapists		8	8	12.1
Registered Nurses	231	120	292.2	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		12	2	12.7
Licensed Practical Nurses	7	4	9.3	Physical Therapy Assistants/Aides		4	3	5.5
Ancillary Nursing Personnel	67	120	103.0	Recreational Therapists		1	0	1.0
Physician Assistants	10	3	12.1	Dietitians & Nutritionists		1	2	2.5
Nurse Practitioners	8	3	8.7	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	12	0	12.0	Social Workers		16	11	23.3
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		54	31	62.4
Health Info Mgmt-Administrators/Technicians	11	1	11.6	All Other Personnel	1	30	60	154.9
Pharmacy Personnel	17	12	24.0					
Clinical Laboratory Personnel	28	3	29.1		Total 7	'51	462	945.8

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

Sheboygan, WI 53081	,		All GMS Ho	spitals	Analysis Are	a	Volume Gr	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	4 Value	Ratio	7 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$439,168,484	51.0%	48.2%	1.06	48.2%	1.06	48.7%	1.05	50.9%	1.00
Medical Assistance	\$108,027,494	12.5%	14.2%	0.88	12.5%	1.01	13.0%	0.97	12.5%	1.00
Commercial	\$279,574,889	32.4%	32.4%	1.00	33.9%	0.96	32.4%	1.00	32.8%	0.99
All Other	\$34,790,099	4.0%	5.2%	0.77	5.4%	0.74	5.9%	0.68	3.8%	1.07
Deductions as % of Total Gros	ss Patient Revenue									
Medicare	\$346,945,810	40.3%	37.1%	1.09	37.4%	1.08	38.0%	1.06	41.5%	0.97
Medical Assistance	\$88,619,065	10.3%	11.2%	0.92	10.1%	1.01	10.4%	0.99	9.9%	1.04
Commercial	\$141,459,488	16.4%	14.9%	1.10	15.8%	1.04	15.8%	1.04	16.1%	1.02
Charity Care	\$7,356,257	0.9%	0.7%	1.17	0.5%	1.61	0.8%	1.06	0.9%	0.92
Bad Debt	\$7,124,856	0.8%	0.8%	0.98	0.8%	1.06	0.8%	1.07	0.6%	1.31
All Other	\$17,340,787	2.0%	3.1%	0.64	3.5%	0.57	3.4%	0.60	2.1%	0.98
Total Deductions	\$608,846,263	70.7%	67.9%	1.04	68.2%	1.04	69.2%	1.02	71.2%	0.99
Other Revenue & Net Gains of										
Other Revenue as % of Tota		4.4%	6.4%	0.69	3.6%	1.21	7.4%	0.60	3.1%	1.40
Net Gains/Losses as % of N		0.5%	11.1%	0.04	14.6%	0.03	7.6%	0.06	N/A	N/A
Expenses as % of Total Exper										
Salary/Fringe Benefits	\$76,206,121	35.4%	41.6%	0.85	43.1%	0.82	40.0%	0.88	36.9%	0.96
Supplies & Services	\$120,592,242	56.0%	52.7%	1.06	50.8%	1.10	54.9%	1.02	56.1%	1.00
Capital Component	\$18,432,967	8.6%	5.7%	1.49	6.2%	1.39	5.1%	1.69	7.0%	1.23
Fiscal Statistics								: : : :		:: <del></del> .
Operating Margin (%)		18.6%	6.4%	2.92	10.1%	1.84	5.8%	3.19	10.7%	1.75
Total Hospital Net Income (%	6)	18.7%	7.1%	2.63	11.6%	1.60	6.3%	2.98	10.6%	1.75
Return on Equity (%)	-,	7.6%	3.1%	2.49	7.9%	0.96	4.7%	1.64	3.8%	2.03
Current Ratio		31.1	2.9	10.82	6.2	5.03	5.7	5.47	26.8	1.16
Days in Net Patient Accounts	s Receivable	54.2	85.9	0.63	54.4	1.00	57.7	0.94	54.3	1.00
Average Payment Period	o i todottubio	24.7	125.5	0.20	44.2	0.56	46.2	0.54	29.1	0.85
Equity Financing (%)		96.3%	57.8%	1.67	79.9%	1.21	72.7%	1.33	92.4%	1.04
Long-Term Debt to Equity Ra	atio	0.0	0.4	0.04	0.1	0.11	0.2	0.08	0.0	0.94
Times Interest Earned	atio	8.0	12.0	0.67	18.0	0.45	12.2	0.66	5.2	1.54
Total Asset Turnover		0.4	0.4	0.96	0.7	0.61	0.7	0.55	0.4	1.16
Average Age of Plant (Years	1	7.7	19.6	0.39	11.5	0.67	13.4	0.57	10.0	0.77
Increase (Decrease) Total N		19.3%	3.9%	4.90	3.8%	5.13	3.5%	5.57	5.8%	3.33
Outpatient Gross Revenue (		73.5%	67.6%	1.09	75.5%	0.97	62.1%	1.18	73.9%	1.00
Net Revenue Statistics	70 OF TOTAL OF TY			1.09	1.3.370		02.170			1.00.
Inpatient Net Revenue per D	)ischarge	\$12,895	\$19,469	0.66	\$14,714	0.88	\$22,156	0.58	\$12,940	1.00
Inpatient Net Revenue per D		\$3,267	\$3,859	0.85	\$3,218	1.02	\$4,083	0.80	\$2,739	1.19
Outpatient Net Revenue per		\$1,538	\$875	1.76	\$732	2.10	\$987	1.56	\$1,353	1.19
		ψ1,556 :	•	-	Ψ1 32	:				1.14
Income State		0		ssets	<b>#070 740 707</b>			ties & Fun	d Balances	0.000.440
Gross Patient Revenue (GPR)	\$861,560,967		sh Equivalents		\$378,716,707		nt Liabilities			3,823,448
Less Deductions	\$608,846,263		t Receivables		\$37,517,553	, .	Term Debt			9,690,304
Net Patient Revenue	\$252,714,704	Other Rece	eivables		-\$303,337		Liabilities			\$265,739
Plus Other Revenue	\$11,669,069	land D. T.		-4 (NI -4)	<b>#045 570 005</b>	Sub	total		\$23	3,779,491
Total Revenue	\$264,383,773		lings & Equipmer	ıı (Net)	\$215,570,935		Aniaka al Erra d B	lanaa	<b>#</b> 000	40 007
Less Expenses	\$215,231,330	Other Asse	eis		\$15,825,730		stricted Fund Ba		\$623	3,548,097
Non-Operating Gains/Losses	\$226,678	T-4. ! A	-		<b>#047.007.500</b>		icted Fund Balaı		<b>AC 1</b> -	\$0 7 007 500
Net Income	\$49,379,121	Total Asset	S		\$647,327,588	lotal	Liabilities & Fun	a Balance	\$647	7,327,588

125 St Nicholas Hospital

3100 Superior Avenue Sheboygan, WI 53081

920-459-8300

Fiscal Year:

Control:

Type: GMS

General Medical & Surgical

Religious Organization

07/01 to 06/30

County: Analysis Area:

Sheboygan Northeastern (4)

Volume Group: 4

		All GMS Ho	spitals	Analysis	Area	Volume G	roup	FY 2023 vs.	2022
				4		4			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									_
Adult Medical-Surgical	39.0%	61.5%	0.63	54.9%	0.71	42.9%	0.91	46.8%	0.83
Obstetrics	16.5%	41.1%	0.40	36.7%	0.04	20.5%	0.81	18.1%	0.91
Pediatrics	0.0%	67.0%	N/A	19.4%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	33.5%	61.6%	0.54	53.2%	0.63	39.2%	0.85	41.7%	0.81
Average Census (Patients)									
Adult Medical-Surgical	11.3	24.9	0.45	24.8	0.46	9.2	1.23	13.6	0.83
Obstetrics	1.5	5.0	0.30	4.3	0.34	1.1	1.34	1.6	0.91
Pediatrics	0.0	1.7	N/A	0.4	N/A	0.0	N/A	0.0	N/A
Total Hospital	16.4	44.9	0.37	44.4	0.37	12.6	1.31	20.4	0.81
Average Length of Stay (Days)									
Adult Medical-Surgical	3.9	4.5	0.85	4.0	0.96	3.7	1.04	3.8	1.02
Obstetrics	2.1	2.4	0.88	2.4	0.88	2.0	1.04	2.1	1.01
Pediatrics	0.0	3.8	N/A	2.9	N/A	2.0	N/A	0.0	N/A
Total Hospital	3.7	4.9	0.77	4.3	0.88	3.8	0.99	3.9	0.95
Surgical Operations									
Inpatient	316	989	0.32	829	0.38	224	1.41	358	0.88
Outpatient	3,407	4,208	0.81	6,019	0.57	2,033	1.68	3,498	0.97
Inpatient as % of All Surgeries	8.5%	19.0%	0.45	12.1%	0.70	9.9%	0.86	9.3%	0.91
Outpatient Visits									
Non-Emergency Visits	62,017	131,799	0.47	197,548	0.31	77,115	0.80	60,606	1.02
Emergency Visits	12,624	16,822	0.75	18,660	0.68	11,550	1.09	12,617	1.00
Full-Time Equivalents (FTEs)									
Administrators	10.6	17.5	0.61	19.4	0.55	10.6	1.00	11.6	0.91
Nurses, Licensed	90.8	232.9	0.39	276.2	0.33	97.4	0.93	99.6	0.91
Ancillary Nursing Personnel	10.2	42.6	0.24	44.0	0.23	15.0	0.68	11.3	0.91
All Other Personnel	127.1	453.0	0.28	479.5	0.27	210.0	0.61	132.1	0.96
Total FTEs	238.7	746.0	0.32	819.1	0.29	333.0	0.72	254.6	0.94
FTEs per 100 Patient Census (Adjusted)									
Administrators	12.9	12.3	1.05	10.2	1.27	15.0	0.86	13.3	0.97
Nurses, Licensed	110.5	163.8	0.67	144.4	0.77	138.1	0.80	114.0	0.97
Ancillary Nursing Personnel	12.5	30.0	0.42	23.0	0.54	21.2	0.59	12.9	0.97
All Other Personnel	154.8	318.6	0.49	250.7	0.62	297.9	0.52	151.2	1.02
Total FTEs	290.6	524.6	0.55	428.2	0.68	472.2	0.62	291.4	1.00
Total Hospital:	Contract with:		Medi	care-certified Sv	wing Beds:		Newborn	Nursery:	

Beds Set Up & Staffed 49
Discharges 1,603
Inpatient Days 5,998

Dentract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

Yes

Medicare-certified Swin
Average Beds Used
Discharges
Inpatient Days
Yes

Newborn Nursery:

0 Bassinets 9
0 Total Births 239
0 Newborn Days 406

# **125 St Nicholas Hospital** Sheboygan, WI 53081

, , , , , , , , , , , , , , , , , , , ,		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	29	1,065	4,127	39.0%	11.3	3.9
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	9	256	543	16.5%	1.5	2.1
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	11	282	1,328	33.1%	3.6	4.7
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Nι	ımber	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Ful	I-Time	Part-Time	FTE
Administrators/Assistant Administrators	10	3	10.6	Surgical Personnel		5	5	7.8
Physicians & Dentists	1	0	1.0	Radiological Services Personnel		4	22	18.4
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		3	9	6.9
Dental Hygienists	0	0	0.0	Occupational Therapists		0	4	3.1
Registered Nurses	44	72	88.4	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		17	5	19.7
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		2	0	2.0
Ancillary Nursing Personnel	5	11	10.2	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		1	2	1.6
Nurse Practitioners	1	3	2.4	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		3	10	8.1
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		23	20	35.2
Pharmacy Personnel	3	8	7.0					
Clinical Laboratory Personnel	10	4	12.4		Total 1	132	185	238.7

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

### 125 St Nicholas Hospital

125 St Nicholas Hospital			_	i	•		•		_	
Sheboygan, WI 53081			All GMS Ho	spitals	Analysis Are	a	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	4 Value	Ratio	4 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	<b>Gross Patient Revenue</b>									
Medicare	\$136,371,383	49.2%	48.2%	1.02	48.2%	1.02	47.9%	1.03	50.7%	0.97
Medical Assistance	\$31,858,266	11.5%	14.2%	0.81	12.5%	0.92	13.8%	0.83	11.0%	1.05
Commercial	\$100,632,289	36.3%	32.4%	1.12	33.9%	1.07	33.5%	1.08	35.1%	1.04
All Other	\$8,075,775	2.9%	5.2%	0.56	5.4%	0.54	4.8%	0.61	3.2%	0.91
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$108,838,153	39.3%	37.1%	1.06	37.4%	1.05	33.7%	1.17	39.3%	1.00
Medical Assistance	\$26,581,989	9.6%	11.2%	0.86	10.1%	0.95	10.5%	0.91	8.7%	1.10
Commercial	\$55,004,291	19.9%	14.9%	1.33	15.8%	1.26	14.1%	1.41	18.1%	1.09
Charity Care	\$91,593	0.0%	0.7%	0.05	0.5%	0.06	0.6%	0.05	0.6%	0.05
Bad Debt	\$1,868,839	0.7%	0.8%	0.80	0.8%	0.87	1.0%	0.65	1.1%	0.60
All Other	\$6,444,823	2.3%	3.1%	0.74	3.5%	0.66	2.9%	0.79	2.6%	0.90
Total Deductions	\$198,829,688	71.8%	67.9%	1.06	68.2%	1.05	62.8%	1.14	70.5%	1.02
Other Revenue & Net Gains of	1	! 9./9								
Other Revenue as % of Total		2.6%	6.4%	0.40	3.6%	0.70	6.2%	0.41	3.9%	0.66
Net Gains/Losses as % of N		N/A	11.1%	N/A	14.6%	N/A	28.7%	N/A	28.4%	N/A
Expenses as % of Total Expe				! \$// }	14.070	! 1//	20.770	! \\'/.\\.	20.770	! 17/7.
Salary/Fringe Benefits	\$20,115,052	24.3%	41.6%	0.58	43.1%	0.56	47.2%	0.51	29.0%	0.84
Supplies & Services	\$58,130,668	70.2%	52.7%	1.33	50.8%	1.38	46.1%	1.52	65.8%	1.07
Capital Component	\$4,571,314	5.5%	5.7%	0.96	6.2%	0.90	6.7%	0.83	5.3%	1.07
Fiscal Statistics	φ4,971,914,		3.7.70	0.90	0.2/0	0.90	0.7.70	0.03	J.J. 70	!.09
		-3.3%	6.4%	N/A	10.1%	N/A	6.7%	N/A	-2.6%	1 27
Operating Margin (%)	2/ \	-3.3 <i>%</i> -1.2%	7.1%		11.6%	N/A	9.1%		-2.0% -3.7%	1.27
Total Hospital Net Income (	76)			N/A				N/A		0.31
Return on Equity (%)		-0.8%	3.1%	N/A	7.9%	N/A	4.6%	N/A	-2.8%	0.29
Current Ratio	ta Dagaissahla	2.2	2.9	0.78	6.2	0.36	14.3	0.16	1.4	1.62
Days in Net Patient Account	is Receivable	48.2	85.9	0.56	54.4	0.89	49.3	0.98	46.3	1.04
Average Payment Period		31.8	125.5	0.25	44.2	0.72	35.0	0.91	48.3	0.66
Equity Financing (%)		87.3%	57.8%	1.51	79.9%	1.09	57.4%	1.52	82.0%	1.06
Long-Term Debt to Equity R	latio	0.1	0.4	0.19	0.1	0.50	0.1	0.57	0.1	0.79
Times Interest Earned		-3.5	12.0	N/A	18.0	N/A	16.7	N/A	-18.0	0.19
Total Asset Turnover		0.7	0.4	1.64	0.7	1.05	0.5	1.43	0.8	0.91
Average Age of Plant (Years		21.2	19.6	1.08	11.5	1.85	11.3	1.88	20.8	1.02
Increase (Decrease) Total N		-1.3%	3.9%	N/A	3.8%	N/A	3.0%	N/A	2.9%	N/A
Outpatient Gross Revenue	(% of Total GPR)	80.5%	67.6%	1.19	75.5%	1.07	82.2%	0.98	76.6%	1.05
Net Revenue Statistics										
Inpatient Net Revenue per I		\$9,617	\$19,469	0.49	\$14,714	0.65	\$12,086	0.80	\$10,854	0.89
Inpatient Net Revenue per I		\$2,640	\$3,859	0.68	\$3,218	0.82	\$3,093	0.85	\$2,749	0.96
Outpatient Net Revenue per	r Visit	\$865	\$875	0.99	\$732	1.18	\$740	1.17	\$842	1.03
Income Stat	ement		As	ssets		:	Liabili	ities & Fun	d Balances	
Gross Patient Revenue (GPR)	\$276,937,711	Cash & Ca	sh Equivalents		-\$106,312	Curre	nt Liabilities		\$6	5,881,535
Less Deductions	\$198,829,688		t Receivables		\$10,324,356		Term Debt			7,257,679
Net Patient Revenue	\$78,108,023	Other Rece			\$850,399	, •	Liabilities			\$400,259
Plus Other Revenue	\$2,049,375				7000,000		total			1,539,473
Total Revenue	\$80,157,399	Land Build	dings & Equipmer	nt (Net)	\$43,962,356				Ψ	.,555,110
Less Expenses	\$82,817,034	Other Asse		( )	\$59,074,745	Unres	stricted Fund Ba	alance	<u></u> \$90	9,566,073
Non-Operating Gains/Losses	\$1,709,060	0 1101 7 1000			Ψου,οι 1,1 το		icted Fund Bala		ΨΟ	\$0,555,575
Net Income	-\$950,576	Total Asset	·e		\$114,105,544		Liabilities & Fur		¢11/	پر 1,105,546
140t III00IIIC	-φ950,570	, Iolai Assel			ψ11 <del>7</del> ,100,0 <del>44</del>	iolai	LIGDIII II CO OCTUI	id Daiailice	ψ114	+, 100,0 <del>4</del> 0

### 179 Indianhead Medical Center/Shell Lake

113 Fourth Avenue, PO Box 300

Shell Lake, WI 54871

715-468-7833

Fiscal Year: 01/01 to 12/31

Type: GMS

Control:

Critical Access Hospital

Other Not-For-Profit

County: Washburn

Analysis Area: Western Lake Superior (7)

0

0

Volume Group: 1

		All GMS Ho	spitals	Analysis 7	Area	Volume G 1	roup	FY 2023 vs	s. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	21.1%	61.5%	0.34	31.6%	0.67	13.7%	1.54	24.4%	0.86
Obstetrics	0.0%	41.1%	N/A	23.2%	N/A	0.0%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	95.3%	N/A	0.0%	N/A
Total Hospital	15.1%	61.6%	0.25	33.6%	0.45	19.0%	0.79	17.6%	0.86
Average Census (Patients)									
Adult Medical-Surgical	2.1	24.9	0.08	6.2	0.34	1.7	1.25	2.4	0.86
Obstetrics	0.0	5.0	N/A	1.0	N/A	0.0	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.3	N/A	0.0	N/A
Total Hospital	2.1	44.9	0.05	7.7	0.27	2.5	0.86	2.5	0.86
Average Length of Stay (Days)									
Adult Medical-Surgical	4.4	4.5	0.98	4.5	0.99	3.5	1.28	4.4	1.02
Obstetrics	0.0	2.4	N/A	2.2	N/A	0.0	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	0.0	N/A	3.2	N/A	0.0	N/A
Total Hospital	4.5	4.9	0.92	4.7	0.94	4.4	1.01	4.3	1.04
Surgical Operations									
Inpatient	0	989	N/A	53	N/A	63	N/A	7	0.00
Outpatient	173	4,208	0.04	1,137	0.15	1,640	0.11	183	0.95
Inpatient as % of All Surgeries	0.0%	19.0%	N/A	4.4%	N/A	3.7%	N/A	3.7%	0.00
Outpatient Visits									
Non-Emergency Visits	17,903	131,799	0.14	38,279	0.47	15,186	1.18	17,315	1.03
Emergency Visits	1,388	16,822	0.08	7,241	0.19	3,910	0.35	1,398	0.99
Full-Time Equivalents (FTEs)									
Administrators	0.0	17.5	N/A	2.3	N/A	1.9	N/A	0.0	N/A
Nurses, Licensed	25.3	232.9	0.11	73.5	0.34	31.3	0.81	27.1	0.93
Ancillary Nursing Personnel	6.0	42.6	0.14	11.3	0.53	6.3	0.95	3.0	2.00
All Other Personnel	50.2	453.0	0.11	164.2	0.31	60.7	0.83	52.4	0.96
Total FTEs	81.4	746.0	0.11	251.4	0.32	100.2	0.81	82.5	0.99
FTEs per 100 Patient Census (Adjusted)									
Administrators	0.0	12.3	N/A	3.5	N/A	12.8	N/A	0.0	N/A
Nurses, Licensed	137.2	163.8	0.84	111.2	1.23	213.7	0.64	158.9	0.86
Ancillary Nursing Personnel	32.6	30.0	1.09	17.1	1.90	43.1	0.76	17.6	1.85
All Other Personnel	272.5	318.6	0.86	248.5	1.10	414.9	0.66	307.4	0.89
Total FTEs	442.3	524.6	0.84	380.3	1.16	684.6	0.65	483.9	0.91
Total Hospital:	Contract with:						Nursery:		
Beds Set Up & Staffed 14	Health Maintenance			verage Beds Us		5	Bassi		0
D: 1		~ Yes	_			-		<b>-</b>	•

Total Hospital:		Contract with:		Medicare-certified Swing Bed	ls:	Newborn Nursery:
Beds Set Up & Staffed	14	Health Maintenance		Average Beds Used	5	Bassinets
Discharges	173	Organization (HMO)	Yes	Discharges	20	Total Births
Inpatient Days	772	Preferred Provider Organization (PPO)	Yes	Inpatient Days	229	Newborn Days

#### 179 Indianhead Medical Center/Shell Lake

Shell Lake, WI 54871

Sileli Lake, Wi 5467 i	Level of	Beds Set Up & Staffed	Discharges &	Patient Days	Occupancy	Average Census	Average Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	10	173	769	21.1%	2.1	4.4
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	5	0	0	0	0.0%	0.0	0.0
Hospice	5	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	5	0	0	0	0.0%	0.0	0.0
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	5	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	2	4	2	3	0.2%	0.0	1.5
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Nu	ımber	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Ful	l-Time	Part-Time	FTE
Administrators/Assistant Administrators	0	0	0.0	Surgical Personnel		0	0	0.0
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		2	1	2.6
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		0	0	0.0
Dental Hygienists	0	0	0.0	Occupational Therapists		2	0	2.0
Registered Nurses	16	0	16.0	Occupational Therapy Assistants/Aides		2	0	2.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		2	0	2.0
Licensed Practical Nurses	7	2	7.4	Physical Therapy Assistants/Aides		2	0	2.0
Ancillary Nursing Personnel	6	0	6.0	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	1	0.2
Nurse Practitioners	1	0	1.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	1	8.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		1	0	1.0
Health Info Mgmt-Administrators/Technicians	3	0	3.0	All Other Personnel		23	5	24.6
Pharmacy Personnel	1	0	1.0					
Clinical Laboratory Personnel	5	0	5.0		Total	77	11	81.4

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

### 179 Indianhead Medical Center/Shell Lake

Shell Lake, WI 54871			All GMS H	ospitals	Analysis /	Area	Volume G	Group	FY 2023 v	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	7 Value	Ratio	1 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$11,131,707	60.2%	48.2%	1.25	52.4%	1.15	44.4%	1.36	61.9%	0.97
Medical Assistance	\$2,781,277	15.1%	14.2%	1.06	16.1%	0.93	14.1%	1.06	14.6%	1.03
Commercial	\$4,278,051	23.2%	32.4%	0.72	25.8%	0.90	37.2%	0.62	22.1%	1.05
All Other	\$285,474	1.5%	5.2%	0.30	5.6%	0.28	4.3%	0.36	1.5%	1.03
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$3,155,066	17.1%	37.1%	0.46	28.7%	0.59	25.2%	0.68	24.2%	0.71
Medical Assistance	\$1,742,543	9.4%	11.2%	0.84	11.1%	0.85	10.0%	0.94	10.4%	0.91
Commercial	\$1,355,065	7.3%	14.9%	0.49	5.9%	1.24	12.1%	0.61	6.9%	1.07
Charity Care	\$3,558	0.0%	0.7%	0.03	0.4%	0.05	0.3%	0.06	0.5%	0.04
Bad Debt	\$262,458	1.4%	0.8%	1.68	1.5%	0.95	0.8%	1.71	1.6%	0.86
All Other	\$21,933	0.1%	3.1%	0.04	2.7%	0.04	3.5%	0.03	0.3%	0.43
Total Deductions	\$6,540,623	35.4%	67.9%	0.52	50.3%	0.70	51.9%	0.68	43.8%	0.81
Other Revenue & Net Gains o	r Losses									
Other Revenue as % of Tota	al Revenue	6.7%	6.4%	1.04	1.5%	4.36	3.9%	1.69	5.5%	1.20
Net Gains/Losses as % of N	let Income	0.0%	11.1%	N/A	27.6%	N/A	5.4%	N/A	0.0%	N/A
Expenses as % of Total Expenses	nses									
Salary/Fringe Benefits	\$6,614,046	48.6%	41.6%	1.17	49.7%	0.98	47.1%	1.03	50.7%	0.96
Supplies & Services	\$6,156,084	45.3%	52.7%	0.86	43.4%	1.04	43.9%	1.03	42.0%	1.08
Capital Component	\$831,875	6.1%	5.7%	1.06	6.9%	0.89	9.0%	0.68	7.3%	0.84
Fiscal Statistics										
Operating Margin (%)		-6.4%	6.4%	N/A	9.6%	N/A	7.7%	N/A	2.9%	N/A
Total Hospital Net Income (9	%)	-6.4%	7.1%	N/A	12.8%	N/A	8.1%	N/A	2.9%	N/A
Return on Equity (%)		-8.6%	3.1%	N/A	1.6%	N/A	8.5%	N/A	3.7%	N/A
Current Ratio		1.2	2.9	0.42	1.3	0.90	2.4	0.50	0.7	1.71
Days in Net Patient Account	s Receivable	49.7	85.9	0.58	276.9	0.18	60.0	0.83	43.2	1.15
Average Payment Period		80.1	125.5	0.64	717.7	0.11	45.4	1.76	155.0	0.52
Equity Financing (%)		0.1%	57.8%	0.00	40.6%	0.00	37.9%	0.00	12.2%	0.01
Long-Term Debt to Equity R	atio	513.9	0.4	1,312.26	0.9	593.99	1.0	499.38	3.1	166.81
Times Interest Earned		-1.8	12.0	N/A	29.2	N/A	7.3	N/A	2.3	N/A
Total Asset Turnover		1.4	0.4	3.17	0.1	11.23	1.0	1.30	1.3	1.07
Average Age of Plant (Years	5)	11.3	19.6	0.58	54.5	0.21	5.6	2.01	9.6	1.17
Increase (Decrease) Total N	et Patient Revenue	5.9%	3.9%	1.49	7.7%	0.76	7.6%	0.78	10.1%	0.59
Outpatient Gross Revenue (	% of Total GPR)	88.7%	67.6%	1.31	88.6%	1.00	83.4%	1.06	85.1%	1.04
Net Revenue Statistics										
Inpatient Net Revenue per D	Discharge	\$12,504	\$19,469	0.64	\$17,278	0.72	\$20,257	0.62	\$9,745	1.28
Inpatient Net Revenue per D	Day	\$2,371	\$3,859	0.61	\$3,301	0.72	\$3,306	0.72	\$1,831	1.29
Outpatient Net Revenue per	Visit	\$507	\$875	0.58	\$1,111	0.46	\$992	0.51	\$500	1.01
Income State	ement	:	<i>,</i>	Assets .		- :	Liabi	lities & Fun	d Balances	
Gross Patient Revenue (GPR)	\$18,476,509	Cash & Ca	sh Equivalents		\$102,83	30 Curre	nt Liabilities			2,878,046
Less Deductions	\$6,540,623		t Receivables		\$1,624,91		Term Debt			6,553,760
Net Patient Revenue	\$11,935,886	Other Rece			\$1,117,79		Liabilities		·	\$0
Plus Other Revenue	\$850,723	:			* ., , .		total		\$	9,431,806
Total Revenue	\$12,786,609	Land. Build	dings & Equipme	ent (Net)	\$5,976,20				Ψ	.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
Less Expenses	\$13,602,005	Other Asse		\ ·-/	\$622,81		stricted Fund B	alance		\$12,752
Non-Operating Gains/Losses	\$0	1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2			¥5==,0		icted Fund Bala			\$0
Net Income	-\$815,396	Total Asset	s		\$9,444,55		Liabilities & Fu		\$	9,444,558
11001110	-ψ010,090	10101710301	.5		ψυ,τττ,υς	, iotai	LIGDINGOO G 1 G	a Dalariot	Ψ	0, 111,000

### 127 Mayo Clinic Health System - Sparta

257

Preferred Provider

Organization (PPO)

310 West Main Street Sparta, WI 54656 608-269-2132

Inpatient Days

Fiscal Year: Type:

Control:

01/01 to 12/31 GMS

Inpatient Days

2,887

Newborn Days

0

Critical Access Hospital
Other Not-For-Profit

County: Monroe

Analysis Area: Southwestern (5B)

Volume Group: 2

		All GMS Ho	ospitals	Analysis 5B	Area	Volume G 2	roup	FY 2023 vs	. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	5.0%	61.5%	0.08	47.2%	0.11	19.5%	0.26	4.3%	1.17
Obstetrics	0.0%	41.1%	N/A	53.6%	N/A	12.6%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	32.3%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	5.0%	61.6%	0.08	51.9%	0.10	19.6%	0.26	4.3%	1.17
Average Census (Patients)									
Adult Medical-Surgical	0.7	24.9	0.03	17.2	0.04	2.6	0.27	0.5	1.49
Obstetrics	0.0	5.0	N/A	4.4	N/A	0.5	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	0.6	N/A	0.0	N/A	0.0	N/A
Total Hospital	0.7	44.9	0.02	28.6	0.02	2.9	0.24	0.5	1.49
Average Length of Stay (Days)									
Adult Medical-Surgical	3.5	4.5	0.76	3.7	0.95	3.6	0.96	5.4	0.65
Obstetrics	0.0	2.4	N/A	2.0	N/A	1.8	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	2.4	N/A	0.0	N/A	0.0	N/A
Total Hospital	3.5	4.9	0.72	4.2	0.82	3.2	1.07	5.4	0.65
Surgical Operations									
Inpatient	0	989	N/A	840	N/A	169	N/A	0	N/A
Outpatient	609	4,208	0.14	3,492	0.17	1,744	0.35	515	1.18
Inpatient as % of All Surgeries	0.0%	19.0%	N/A	19.4%	N/A	8.9%	N/A	0.0%	N/A
Outpatient Visits					0.00	00.500			
Non-Emergency Visits	48,940	131,799	0.37	137,645	0.36	28,500	1.72	50,692	0.97
Emergency Visits	8,739	16,822	0.52	15,585	0.56	5,439	1.61	8,498	1.03
Full-Time Equivalents (FTEs)				40.0	0.05	5.0			
Administrators	0.6	17.5	0.03	13.0	0.05	5.9	0.10	0.0	N/A
Nurses, Licensed	48.7	232.9	0.21	152.9	0.32	39.4	1.24	33.1	1.47
Ancillary Nursing Personnel	10.9	42.6	0.26	23.1	0.47	6.0	1.82	7.1	1.54
All Other Personnel	105.0	453.0	0.23	424.9	0.25	78.1	1.34	79.4	1.32
Total FTEs	165.2	746.0	0.22	613.9	0.27	129.4	1.28	119.6	1.38
FTEs per 100 Patient Census (Adjus	sted)	40.0	0.64	7.0	0.98	20.0	0.25	0.0	NI/A
Administrators	7.4	12.3	0.61	7.6	6.76	29.9		0.0	N/A
Nurses, Licensed	603.9	163.8	3.69	89.3	10.02	199.9	3.02 4.46	643.4 137.4	0.94
Ancillary Nursing Personnel	135.6	30.0	4.52	13.5		30.4	4.46 3.28		0.99
All Other Personnel	1,302.2	318.6	4.09	248.3	5.24 5.71	396.6	3.28 3.12	1,542.7	0.84
Total FTEs	2,049.1	524.6	3.91	358.8		656.8		2,323.5	0.88
Total Hospital:	Contract with:		Medicare-certified Swing Beds: Newborn Nursery				0		
•	4 Health Maintenance	Vaa		verage Beds Us	ea	8	Bassi		0
Discharges 7	4 Organization (HM	O) 100	) Yes Discharges		223	Total I		0	

Yes

# 127 Mayo Clinic Health System - Sparta Sparta, WI 54656

	Level of	Beds Set Up & Staffed	Discharges &	Patient Days	Occupancy	Average Census	Average Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	14	74	257	5.0%	0.7	3.5
Orthopedic	3	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	3	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	3	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	3	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	3	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	0	1	0.6	Surgical Personnel		0	0	0.0
Physicians & Dentists	12	9	16.2	Radiological Services Personnel		4	9	9.6
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		0	18	4.1
Dental Hygienists	0	0	0.0	Occupational Therapists		2	2	2.9
Registered Nurses	12	48	35.1	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		3	3	4.7
Licensed Practical Nurses	5	8	9.2	Physical Therapy Assistants/Aides		1	0	1.0
Ancillary Nursing Personnel	4	18	10.9	Recreational Therapists		0	0	0.0
Physician Assistants	2	2	2.4	Dietitians & Nutritionists		0	1	0.5
Nurse Practitioners	1	5	3.8	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	1	0.5	Social Workers		6	1	6.4
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		9	19	19.3
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		13	9	17.8
Pharmacy Personnel	1	5	2.6					
Clinical Laboratory Personnel	7	3	9.0		Total	85	173	165.2

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

## 127 Mayo Clinic Health System - Sparta

Sparta, WI 54656			All GMS Ho	ospitals	Analysis A	∖rea	Volume G	iroup	FY 2023 v	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	5B Value	Ratio	2 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$45,015,022	49.5%	48.2%	1.03	47.0%	1.05	47.8%	1.04	47.1%	1.05
Medical Assistance	\$13,183,465	14.5%	14.2%	1.02	10.2%	1.42	12.9%	1.13	14.5%	1.00
Commercial	\$23,091,717	25.4%	32.4%	0.78	34.4%	0.74	35.2%	0.72	28.0%	0.91
All Other	\$9,710,109	10.7%	5.2%	2.04	8.4%	1.27	4.2%	2.54	10.4%	1.03
Deductions as % of Total Gro										
Medicare	\$28,183,215	31.0%	37.1%	0.84	34.0%	0.91	28.9%	1.07	25.8%	1.20
Medical Assistance	\$7,169,529	7.9%	11.2%	0.70	8.1%	0.97	8.0%	0.98	8.3%	0.95
Commercial	\$4,608,393	5.1%	14.9%	0.34	15.7%	0.32	13.7%	0.37	6.2%	0.81
Charity Care	\$1,093,927	1.2%	0.7%	1.65	1.1%	1.11	0.6%	2.12	0.8%	1.50
Bad Debt	\$2,222,253	2.4%	0.8%	2.88	0.9%	2.70	0.8%	2.96	2.0%	1.20
All Other	\$5,386,541	5.9%	3.1%	1.89	6.3%	0.94	5.2%	1.13	5.7%	1.04
Total Deductions	\$48,663,858	53.5%	67.9%	0.79	66.1%	0.81	57.3%	0.93	48.8%	1.10
Other Revenue & Net Gains o										
Other Revenue as % of Tota		0.8%	6.4%	0.13	22.5%	0.04	2.9%	0.27	0.7%	1.18
Net Gains/Losses as % of N	et Income	0.0%	11.1%	N/A	110.0%	N/A	7.9%	N/A	0.0%	N/A
Expenses as % of Total Exper										
Salary/Fringe Benefits	\$21,203,157	53.4%	41.6%	1.28	54.1%	0.99	41.9%	1.27	52.2%	1.02
Supplies & Services	\$17,309,472	43.6%	52.7%	0.83	41.9%	1.04	51.7%	0.84	43.4%	1.00
Capital Component	\$1,224,853	3.1%	5.7%	0.54	4.0%	0.77	6.4%	0.48	4.4%	0.71
Fiscal Statistics										
Operating Margin (%)		6.9%	6.4%	1.08	-0.2%	N/A	12.9%	0.53	4.9%	1.40
Total Hospital Net Income (9	<b>%</b> )	6.9%	7.1%	0.97	2.0%	3.45	13.9%	0.50	4.9%	1.40
Return on Equity (%)	,	11.2%	3.1%	3.67	1.6%	6.93	1.2%	9.57	8.8%	1.27
Current Ratio		80.2	2.9	27.93	31.1	2.58	1.0	80.73	13.3	6.04
Days in Net Patient Account	s Receivable	104.6	85.9	1.22	60.3	1.73	442.3	0.24	69.2	1.51
Average Payment Period		1.8	125.5	0.01	10.3	0.17	1183.6	0.00	9.0	0.20
Equity Financing (%)		81.9%	57.8%	1.42	87.7%	0.93	33.2%	2.46	76.2%	1.07
Long-Term Debt to Equity R	atio	0.0	0.4	N/A	0.1	N/A	1.2	N/A	0.0	N/A
Times Interest Earned		3,989.4	12.0	331.54	12.7	314.14	46.5	85.74	4.5	896.20
Total Asset Turnover		1.6	0.4	3.81	0.8	2.06	0.1	19.45	1.8	0.90
Average Age of Plant (Years	s)	16.2	19.6	0.83	10.0	1.63	99.6	0.16	15.8	1.03
Increase (Decrease) Total N		-5.3%	3.9%	N/A	-2.2%	2.44	20.1%	N/A	5.8%	N/A
Outpatient Gross Revenue (		91.2%	67.6%	1.35	82.8%	1.10	85.5%	1.07	90.3%	1.01
Net Revenue Statistics	70 00 10 00 00 10 7 1 1 1 1 1 1 1 1 1 1									
Inpatient Net Revenue per D	)ischarge	\$24,886	\$19,469	1.28	\$19,060	1.31	\$16,973	1.47	\$36,145	0.69
Inpatient Net Revenue per D		\$2,262	\$3,859	0.59	\$4,078	0.55	\$3,576	0.63	\$2,514	0.90
Outpatient Net Revenue per		\$636	\$875	0.73	\$880	0.72	\$948	0.67	\$624	1.02
Income State		;	*	ssets	Ψοσο	;	*		d Balances	1.02
Gross Patient Revenue (GPR)	\$91,000,313	Cash & Ca	sh Equivalents	33613	\$41	0 Curre	nt Liabilities	ities & i uii	u Dalances	\$189,895
Less Deductions	\$48,663,858		t Receivables		\$12,127,93		Term Debt			\$0
Net Patient Revenue	\$42,336,455	Other Rece			\$25,82	, .	Liabilities		¢	4,558,791
Plus Other Revenue	\$344,494	Calci Nece	5.1445103		Ψ20,02		total			4,748,686
Total Revenue	\$42,680,949	Land Ruile	lings & Equipme	nt (Net)	\$10,985,50		total		Ψ	¬,1 <del>¬</del> 0,000
Less Expenses	\$39,737,482	Other Asse	•	11. (1401)	\$3,104,90		stricted Fund Ba	alance	¢2	1,495,881
Non-Operating Gains/Losses	\$09,737,462 \$0	Culei Asse	,,,,		ψυ, τυ <del>4</del> ,90		icted Fund Bala		ΨΖ	\$22,579
Net Income	\$2,943,467	Total Asset	·e		\$26,244,56		Liabilities & Fur		¢o	6,244,567
NET HICOINE	<b>⊅∠,943,467</b>	Total Asset	.5		Φ∠0,∠44,50	i iotal	LIADIIILI <del>U</del> S & FUI	iu Daiaiice	\$2	0,244,307

**128 Spooner Health** 1280 Chandler Drive Spooner, WI 54801

Discharges .

Inpatient Days

337

1,463

715-635-2111

Fiscal Year: Type:

Control:

04/01 to 03/31

GMS Critical Access Hospital

Other Not-For-Profit

County: Analysis Area:

35

598

Total Births

Newborn Days

0

0

Washburn Western Lake Superior (7)

Volume Group: 2

		All GMS Ho	ospitals	Analysis	Area	Volume G	Group	FY 2023 v	s. 2022
				7		2			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	19.3%	61.5%	0.31	31.6%	0.61	19.5%	0.99	16.7%	1.15
Obstetrics	0.0%	41.1%	N/A	23.2%	N/A	12.6%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	20.0%	61.6%	0.33	33.6%	0.60	19.6%	1.02	18.5%	1.09
Average Census (Patients)									
Adult Medical-Surgical	3.9	24.9	0.15	6.2	0.62	2.6	1.49	3.3	1.15
Obstetrics	0.0	5.0	N/A	1.0	N/A	0.5	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	4.0	44.9	0.09	7.7	0.52	2.9	1.39	3.7	1.09
Average Length of Stay (Days)									
Adult Medical-Surgical	4.3	4.5	0.94	4.5	0.95	3.6	1.17	4.6	0.93
Obstetrics	0.0	2.4	N/A	2.2	N/A	1.8	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	4.3	4.9	0.89	4.7	0.92	3.2	1.34	4.5	0.97
Surgical Operations									
Inpatient	11	989	0.01	53	0.21	169	0.06	3	3.67
Outpatient	430	4,208	0.10	1,137	0.38	1,744	0.25	380	1.13
Inpatient as % of All Surgeries	2.5%	19.0%	0.13	4.4%	0.56	8.9%	0.28	0.8%	3.18
Outpatient Visits									
Non-Emergency Visits	24,067	131,799	0.18	38,279	0.63	28,500	0.84	24,271	0.99
Emergency Visits	7,151	16,822	0.43	7,241	0.99	5,439	1.31	6,873	1.04
Full-Time Equivalents (FTEs)									
Administrators	3.0	17.5	0.17	2.3	1.28	5.9	0.51	3.0	1.00
Nurses, Licensed	27.7	232.9	0.12	73.5	0.38	39.4	0.70	32.1	0.87
Ancillary Nursing Personnel	2.8	42.6	0.07	11.3	0.25	6.0	0.47	3.0	0.93
All Other Personnel	81.9	453.0	0.18	164.2	0.50	78.1	1.05	82.5	0.99
Total FTEs	115.4	746.0	0.15	251.4	0.46	129.4	0.89	120.6	0.96
FTEs per 100 Patient Census (Adjusted)									
Administrators	9.8	12.3	0.80	3.5	2.76	29.9	0.33	10.7	0.92
Nurses, Licensed	90.5	163.8	0.55	111.2	0.81	199.9	0.45	114.2	0.79
Ancillary Nursing Personnel	9.1	30.0	0.30	17.1	0.53	30.4	0.30	10.8	0.85
All Other Personnel	267.3	318.6	0.84	248.5	1.08	396.6	0.67	294.1	0.91
Total FTEs	376.7	524.6	0.72	380.3	0.99	656.8	0.57	429.8	0.88
Total Hospital:	Contract with:			care-certified S				Nursery:	
Beds Set Up & Staffed 20	Health Maintenance	yes	Α	verage Beds Us	ed	3	Bassi	nets	0

Yes

Yes

Discharges

Inpatient Days

Organization (HMO)

Organization (PPO)

Preferred Provider

# **128 Spooner Health** Spooner, WI 54801

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	03/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	20	330	1,406	19.3%	3.9	4.3
Orthopedic	5	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	4	0	0	0	0.0%	0.0	0.0
Hospice	4	0	5	41	0.0%	0.1	8.2
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	5	0	0	0	0.0%	0.0	0.0
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	5	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	2	0	4_	16	0.0%	0.0	4.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	I	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	3	0	3.0	Surgical Personnel		1	0	1.0
Physicians & Dentists	4	1	4.0	Radiological Services Personnel		9	3	10.3
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		0	1	8.0
Dental Hygienists	0	0	0.0	Occupational Therapists		2	0	2.0
Registered Nurses	22	11	24.9	Occupational Therapy Assistants/Aides		0	1	0.9
Certified Nurse Midwives	0	0	0.0	Physical Therapists		4	1	4.8
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		3	2	4.0
Ancillary Nursing Personnel	0	4	2.8	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	0	1	0.9	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	2	1	2.0	Social Workers		1	0	1.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		5	3	6.6
Health Info Mgmt-Administrators/Technicians	1	1	1.9	All Other Personnel		29	4	30.7
Pharmacy Personnel	5	2	5.0					
Clinical Laboratory Personnel	7	1	7.0		Total	100	37	115.4

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 128 Spooner Health

128 Spooner Health			-	ı			İ			
Spooner, WI 54801			All GMS Ho	spitals	Analysis Are	a	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	Value	Ratio	2 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total										
Medicare	\$37,692,694	57.8%	48.2%	1.20	52.4%	1.10	47.8%	1.21	56.1%	1.03
Medical Assistance	\$10,181,570	15.6%	14.2%	1.10	16.1%	0.97	12.9%	1.21	16.1%	0.97
Commercial	\$13,121,536	20.1%	32.4%	0.62	25.8%	0.78	35.2%	0.57	20.1%	1.00
All Other	\$4,215,029	6.5%	5.2%	1.24	5.6%	1.15	4.2%	1.54	7.6%	0.85
Deductions as % of Total Gros										
Medicare	\$18,239,699	28.0%	37.1%	0.75	28.7%	0.97	28.9%	0.97	27.3%	1.02
Medical Assistance	\$8,235,445	12.6%	11.2%	1.13	11.1%	1.14	8.0%	1.57	13.5%	0.94
Commercial	\$2,158,751	3.3%	14.9%	0.22	5.9%	0.56	13.7%	0.24	3.5%	0.94
Charity Care	\$286,666	0.4%	0.7%	0.60	0.4%	1.09	0.6%	0.78	0.4%	1.00
Bad Debt	\$712,976	1.1%	0.8%	1.29	1.5%	0.73	0.8%	1.33	0.8%	1.43
All Other	\$2,588,300	4.0%	3.1%	1.27	2.7%	1.49	5.2%	0.76	5.2%	0.76
Total Deductions	\$32,221,837	49.4%	67.9%	0.73	50.3%	0.98	57.3%	0.86	50.8%	0.97
Other Revenue & Net Gains o	r Losses									
Other Revenue as % of Tota		1.4%	6.4%	0.22	1.5%	0.91	2.9%	0.47	3.1%	0.44
Net Gains/Losses as % of N	et Income	81.2%	11.1%	7.33	27.6%	2.94	7.9%	10.30	66.2%	1.23
Expenses as % of Total Exper	1Ses									
Salary/Fringe Benefits	\$11,962,513	36.1%	41.6%	0.87	49.7%	0.73	41.9%	0.86	37.5%	0.96
Supplies & Services	\$18,310,719	55.3%	52.7%	1.05	43.4%	1.27	51.7%	1.07	52.1%	1.06
Capital Component	\$2,856,925	8.6%	5.7%	1.50	6.9%	1.25	6.4%	1.34	10.4%	0.83
Fiscal Statistics										
Operating Margin (%)		1.0%	6.4%	0.15	9.6%	0.10	12.9%	0.07	1.7%	0.58
Total Hospital Net Income (%	<b>%</b> )	4.9%	7.1%	0.69	12.8%	0.39	13.9%	0.35	4.8%	1.03
Return on Equity (%)	,	2.8%	3.1%	0.90	1.6%	1.73	1.2%	2.35	2.3%	1.19
Current Ratio		1.3	2.9	0.44	1.3	0.93	1.0	1.26	1.2	1.01
Days in Net Patient Account	s Receivable	33.6	85.9	0.39	276.9	0.12	442.3	0.08	33.6	1.00
Average Payment Period		57.5	125.5	0.46	717.7	0.08	1183.6	0.05	90.8	0.63
Equity Financing (%)		65.8%	57.8%	1.14	40.6%	1.62	33.2%	1.98	63.9%	1.03
Long-Term Debt to Equity Ra	atio	0.4	0.4	0.97	0.9	0.44	1.2	0.33	0.4	0.97
Times Interest Earned		4.6	12.0	0.38	29.2	0.16	46.5	0.10	3.4	1.35
Total Asset Turnover		0.5	0.4	1.26	0.1	4.46	0.1	6.43	0.5	1.15
Average Age of Plant (Years	3)	8.0	19.6	0.41	54.5	0.15	99.6	0.08	6.9	1.17
Increase (Decrease) Total N		10.0%	3.9%	2.53	7.7%	1.29	20.1%	0.50	15.5%	0.64
Outpatient Gross Revenue (		86.7%	67.6%	1.28	88.6%	0.98	85.5%	1.01	87.3%	0.99
Net Revenue Statistics						9.99				
Inpatient Net Revenue per D	)ischarge	\$18,346	\$19,469	0.94	\$17,278	1.06	\$16,973	1.08	\$14,731	1.25
Inpatient Net Revenue per D		\$3,245	\$3,859	0.84	\$3,301	0.98	\$3,576	0.91	\$3,041	1.07
Outpatient Net Revenue per		\$860	\$875	0.98	\$1,111	0.77	\$948	0.91	\$826	1.04
Income State		;		sets	Ψ.,	;	•		d Balances	
Gross Patient Revenue (GPR)	\$65,210,829	Cash & Ca	sh Equivalents	3613	\$1,957,879	Curre	ent Liabilities	ties & i uii		4,905,444
Less Deductions	\$32,221,837		Receivables		\$3,039,903		-Term Debt			5,542,269
Net Patient Revenue	\$32,988,992	Other Rece			\$127,396		· Liabilities			\$811,194
Plus Other Revenue	\$463,857	Culei Nece	PINADICS		ψ121,390		ototal			1,258,907
Total Revenue	\$33,452,851	Land Ruild	lings & Equipmer	nt (Net)	\$21,085,634	Sur	notal .		ΨΖ	1,200,907
Less Expenses	\$33,130,157	Other Asse	•	it (1 <b>1</b> 01)	\$36,022,788	Unros	stricted Fund Ba	lance	Φ <i>Λ</i> (	0,974,693
Non-Operating Gains/Losses	\$1,391,102	Culci Asse	10		ψυυ,υΖΖ,100		icted Fund Bala		φ40	\$0
Net Income	\$1,713,796	Total Asset	c		¢62 222 600		Liabilities & Fun		<b>የ</b> ድ′	ە 2,233,600
NECHICOME	\$1,713,790	Total Asset	5		\$62,233,600	Total	LIADIIIII <del>US</del> & FUN	u Dalance	\$0∠	1,233,000

129 St Croix Health

235 State Street St Croix Falls, WI 54024

715-483-3261

Fiscal Year: Type:

01/01 to 12/31 GMS

Polk

Critical Access Hospital

Analysis Area: Volume Group:

County:

West Central (5A)

	•	
Control:	Other Not-For-Profit	

1.10 1.00 0.20 1		All GMS Ho	nenitale	Analysis	Δτρο	Volume G	roun	FY 2023 v	/s 2022
		7 til Olvio i ic	ospitais	5A	/ (I Ca	5	Тоир	1 1 2020 (	73. ZUZZ
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	63.9%	61.5%	1.04	56.8%	1.13	54.8%	1.17	55.6%	1.15
Obstetrics	26.5%	41.1%	0.65	34.7%	0.03	34.5%	0.77	37.2%	0.71
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	53.1%	61.6%	0.86	54.3%	0.98	59.6%	0.89	57.0%	0.93
Average Census (Patients)									
Adult Medical-Surgical	12.1	24.9	0.49	12.6	0.96	15.8	0.77	10.6	1.15
Obstetrics	1.1	5.0	0.21	2.6	0.41	2.9	0.36	1.5	0.71
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	13.3	44.9	0.30	18.5	0.72	29.6	0.45	14.2	0.93
Average Length of Stay (Days)									
Adult Medical-Surgical	4.1	4.5	0.91	4.3	0.96	4.2	1.00	2.9	1.45
Obstetrics	1.8	2.4	0.74	2.3	0.78	2.3	0.77	2.2	0.82
Pediatrics	0.0	3.8	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	3.7	4.9	0.76	4.4	0.84	4.4	0.85	3.4	1.08
Surgical Operations									
Inpatient	337	989	0.34	358	0.94	409	0.82	343	0.98
Outpatient	2,264	4,208	0.54	2,715	0.83	2,735	0.83	1,359	1.67
Inpatient as % of All Surgeries	13.0%	19.0%	0.68	11.6%	1.11	13.0%	1.00	20.2%	0.64
Outpatient Visits								<del></del>	
Non-Emergency Visits	161,013	131,799	1.22	80,185	2.01	92,528	1.74	199,487	0.81
Emergency Visits	11,245	16,822	0.67	8,854	1.27	17,976	0.63	12,160	0.92
Full-Time Equivalents (FTEs)									
Administrators	27.0	17.5	1.54	10.4	2.60	12.7	2.12	24.1	1.12
Nurses, Licensed	94.3	232.9	0.40	132.4	0.71	137.2	0.69	118.2	0.80
Ancillary Nursing Personnel	13.1	42.6	0.31	20.9	0.63	29.9	0.44	12.1	1.08
All Other Personnel	291.6	453.0	0.64	273.9	1.06	239.1	1.22	457.6	0.64
Total FTEs	426.0	746.0	0.57	437.6	0.97	418.9	1.02	612.0	0.70
FTEs per 100 Patient Census (Adjusted)									
Administrators	23.4	12.3	1.90	13.2	1.77	10.9	2.14	19.0	1.23
Nurses, Licensed	81.6	163.8	0.50	167.9	0.49	117.7	0.69	93.4	0.87
Ancillary Nursing Personnel	11.3	30.0	0.38	26.5	0.43	25.6	0.44	9.6	1.18
All Other Personnel	252.2	318.6	0.79	347.5	0.73	205.0	1.23	361.6	0.70
Total FTEs	368.5	524.6	0.70	555.1	0.66	359.2	1.03	483.6	0.76
Total Hospital:	Contract with:	Medicare-certified Swing Beds: Newborn N							
Beds Set Up & Staffed 25	Health Maintenance			verage Beds Us		1	Bassi	•	6
Discharges 1 200	Onneriantian (LIMC	、、Yes		Viceborge			Total		210

Discharges 1,308 Inpatient Days 4,849

Organization (HMO) Preferred Provider Organization (PPO)

Yes Yes Discharges 9 Inpatient Days 108

Total Births 219 Newborn Days 397

#### 129 St Croix Health

St Croix Falls, WI 54024

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	19	1,069	4,434	63.9%	12.1	4.1
Orthopedic	4	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	5	0	0	0	0.0%	0.0	0.0
Hospice	5	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	5	0	0	0	0.0%	0.0	0.0
Obstetrics	1	4	217	387	26.5%	1.1	1.8
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	1	2	13	28	3.8%	0.1	2.2
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	27	0	27.0	Surgical Personnel		5	2	6.0
Physicians & Dentists	31	3	32.8	Radiological Services Personnel		16	12	21.7
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		1	2	1.4
Dental Hygienists	0	0	0.0	Occupational Therapists		2	4	3.7
Registered Nurses	40	67	73.3	Occupational Therapy Assistants/Aides		0	2	0.7
Certified Nurse Midwives	1	0	1.0	Physical Therapists		7	4	9.6
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		2	1	2.2
Ancillary Nursing Personnel	10	8	13.1	Recreational Therapists		0	0	0.0
Physician Assistants	5	5	9.0	Dietitians & Nutritionists		2	0	2.0
Nurse Practitioners	13	2	14.0	Psychologists		2	1	2.5
Certified Registered Nurse Anesthetists	6	0	6.0	Social Workers		2	1	2.5
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		41	12	47.0
Health Info Mgmt-Administrators/Technicians	8	4	10.5	All Other Personnel		94	27	109.0
Pharmacy Personnel	10	3	11.2					
Clinical Laboratory Personnel	16	6	19.0		Total	341	167	426.0

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 129 St Croix Health

St Croix Falls, WI 54024			All GMS Ho	spitals	Analysis Are	a	Volume Gr	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	5A Value	Ratio	5 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$121,446,285	52.5%	48.2%	1.09	51.7%	1.02	51.3%	1.02	50.4%	1.04
Medical Assistance	\$30,057,435	13.0%	14.2%	0.91	12.2%	1.07	15.3%	0.85	12.7%	1.03
Commercial	\$75,653,155	32.7%	32.4%	1.01	31.5%	1.04	29.5%	1.11	32.7%	1.00
All Other	\$4,105,043	1.8%	5.2%	0.34	4.7%	0.38	3.8%	0.47	4.3%	0.42
Deductions as % of Total Gros	ss Patient Revenue									
Medicare	\$61,396,278	26.5%	37.1%	0.72	34.8%	0.76	39.7%	0.67	28.8%	0.92
Medical Assistance	\$21,406,030	9.3%	11.2%	0.83	8.8%	1.05	12.1%	0.76	7.1%	1.31
Commercial	\$24,471,280	10.6%	14.9%	0.71	10.5%	1.01	13.1%	0.81	9.4%	1.13
Charity Care	\$355,086	0.2%	0.7%	0.21	0.4%	0.41	0.8%	0.19	0.3%	0.54
Bad Debt	\$1,902,463	0.8%	0.8%	0.97	1.1%	0.72	1.2%	0.69	0.4%	1.96
All Other	\$6,098,841	2.6%	3.1%	0.84	3.0%	0.87	2.2%	1.18	1.8%	1.51
Total Deductions	\$115,629,978	50.0%	67.9%	0.74	58.7%	0.85	69.2%	0.72	47.7%	1.05
Other Revenue & Net Gains o	r Losses									
Other Revenue as % of Tota	l Revenue	15.7%	6.4%	2.45	4.2%	3.76	3.8%	4.10	1.9%	8.45
Net Gains/Losses as % of N	et Income	N/A	11.1%	N/A	33.8%	N/A	15.2%	N/A	87.6%	N/A
Expenses as % of Total Exper	ises į									
Salary/Fringe Benefits	\$73,707,877	51.1%	41.6%	1.23	48.8%	1.05	40.1%	1.28	53.6%	0.95
Supplies & Services	\$65,842,999	45.7%	52.7%	0.87	46.5%	0.98	54.4%	0.84	42.4%	1.08
Capital Component	\$4,590,790	3.2%	5.7%	0.55	4.7%	0.68	5.5%	0.58	4.0%	0.80
Fiscal Statistics										
Operating Margin (%)		-5.1%	6.4%	N/A	4.9%	N/A	5.0%	N/A	0.4%	N/A
Total Hospital Net Income (%	6)	-4.7%	7.1%	N/A	7.2%	N/A	5.8%	N/A	3.3%	N/A
Return on Equity (%)		-6.6%	3.1%	N/A	1.3%	N/A	2.3%	N/A	3.6%	N/A
Current Ratio		4.0	2.9	1.40	1.1	3.56	2.8	1.43	5.2	0.77
Days in Net Patient Accounts	s Receivable	68.0	85.9	0.79	210.1	0.32	86.5	0.79	45.9	1.48
Average Payment Period		38.7	125.5	0.31	460.7	0.08	128.9	0.30	44.1	0.88
Equity Financing (%)		83.8%	57.8%	1.45	38.6%	2.17	62.5%	1.34	81.8%	1.02
Long-Term Debt to Equity Ra	atio	0.0	0.4	0.01	0.9	0.00	0.3	0.01	0.0	0.50
Times Interest Earned		-28.0	12.0	N/A	22.9	N/A	12.9	N/A	117.9	N/A
Total Asset Turnover		1.4	0.4	3.27	0.2	7.87	0.4	3.54	1.1	1.31
Average Age of Plant (Years		12.8	19.6	0.65	56.0	0.23	21.5	0.60	11.1	1.15
Increase (Decrease) Total N		-1.1%	3.9%	N/A	7.4%	N/A	0.2%	N/A	5.9%	N/A
Outpatient Gross Revenue (	% of Total GPR)	88.5%	67.6%	1.31	76.6%	1.16	74.2%	1.19	88.3%	1.00
Net Revenue Statistics										
Inpatient Net Revenue per D		\$13,064	\$19,469	0.67	\$17,024	0.77	\$12,524	1.04	\$8,935	1.46
Inpatient Net Revenue per D		\$3,477	\$3,859	0.90	\$3,633	0.96	\$2,770	1.26	\$2,467	1.41
Outpatient Net Revenue per	Visit	\$582	\$875	0.67	\$979	0.59	\$766	0.76	\$493	1.18
Income State	ement		As	sets			Liabili	ties & Fund	d Balances	
Gross Patient Revenue (GPR)	\$231,261,918	Cash & Ca	sh Equivalents		\$27,225,600	Curre	nt Liabilities		\$14	1,886,692
Less Deductions	\$115,629,978		Receivables		\$21,537,729		Term Debt			\$353,834
Net Patient Revenue	\$115,631,940	Other Rece	eivables		\$1,635,225		Liabilities			\$726,131
Plus Other Revenue	\$21,547,506					Sub	total		\$15	5,966,657
Total Revenue	\$137,179,446	Land, Build	lings & Equipmer	nt (Net)	\$32,267,228	:				
Less Expenses	\$144,141,666	Other Asse	ts		\$15,656,808	Unres	tricted Fund Ba	lance	\$82	2,355,933
Non Operating Cainell acces	\$498,103					Restri	cted Fund Balaı	nce		\$0
Non-Operating Gains/Losses	ψ <del>4</del> 90, 103					, INCOUR	otoa i ana balai	100		ΨΟ

### 130 Aspirus Stanley Hospital

1120 Pine Street Stanley, WI 54768 715-644-5571 Fiscal Year: Type:

Control:

07/01 to 06/30 GMS

Critical Access Hospital

Other Not-For-Profit

Anal

Clark

Analysis Area: West Central (5A)

Volume Group:

County:

		All GMS Ho	ospitals	Analysis 5A	Area	Volume G 1	roup	FY 2023 vs	. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	12.3%	61.5%	0.20	56.8%	0.22	13.7%	0.90	15.0%	0.82
Obstetrics	0.0%	41.1%	N/A	34.7%	N/A	0.0%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	95.3%	N/A	0.0%	N/A
Total Hospital	12.3%	61.6%	0.20	54.3%	0.23	19.0%	0.65	15.0%	0.82
Average Census (Patients)									
Adult Medical-Surgical	1.6	24.9	0.06	12.6	0.13	1.7	0.95	1.9	0.82
Obstetrics	0.0	5.0	N/A	2.6	N/A	0.0	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.3	N/A	0.0	N/A
Total Hospital	1.6	44.9	0.04	18.5	0.09	2.5	0.65	1.9	0.82
Average Length of Stay (Days)									
Adult Medical-Surgical	3.6	4.5	0.79	4.3	0.83	3.5	1.03	4.1	0.87
Obstetrics	0.0	2.4	N/A	2.3	N/A	0.0	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	0.0	N/A	3.2	N/A	0.0	N/A
Total Hospital	3.6	4.9	0.74	4.4	0.81	4.4	0.81	4.1	0.87
Surgical Operations									
Inpatient	6	989	0.01	358	0.02	63	0.10	2	3.00
Outpatient	472	4,208	0.11	2,715	0.17	1,640	0.29	427	1.11
Inpatient as % of All Surgeries	1.3%	19.0%	0.07	11.6%	0.11	3.7%	0.34	0.5%	2.69
Outpatient Visits									
Non-Emergency Visits	13,508	131,799	0.10	80,185	0.17	15,186	0.89	15,525	0.87
Emergency Visits	2,670	16,822	0.16	8,854	0.30	3,910	0.68	2,501	1.07
Full-Time Equivalents (FTEs)									
Administrators	3.0	17.5	0.17	10.4	0.29	1.9	1.60	10.0	0.30
Nurses, Licensed	17.6	232.9	0.08	132.4	0.13	31.3	0.56	15.6	1.13
Ancillary Nursing Personnel	5.2	42.6	0.12	20.9	0.25	6.3	0.83	4.3	1.22
All Other Personnel	35.6	453.0	0.08	273.9	0.13	60.7	0.59	37.0	0.96
Total FTEs	61.5	746.0	0.08	437.6	0.14	100.2	0.61	66.9	0.92
FTEs per 100 Patient Census (Adjusted)									
Administrators	27.1	12.3	2.21	13.2	2.06	12.8	2.11	71.5	0.38
Nurses, Licensed	159.2	163.8	0.97	167.9	0.95	213.7	0.74	111.6	1.43
Ancillary Nursing Personnel	47.3	30.0	1.58	26.5	1.78	43.1	1.10	30.7	1.54
All Other Personnel	322.2	318.6	1.01	347.5	0.93	414.9	0.78	264.6	1.22
Total FTEs	555.7	524.6	1.06	555.1	1.00	684.6	0.81	478.4	1.16
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	Nursery:	

Total Hospital:

Beds Set Up & Staffed 13
Discharges 163
Inpatient Days 584

Contract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

Yes Yes Medicare-certified Swing Beds: Average Beds Used Discharges Inpatient Days

2 Bassinets
45 Total Births
789 Newborn Days

0 0 ays 0

# **130 Aspirus Stanley Hospital** Stanley, WI 54768

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	13	163	584	12.3%	1.6	3.6
Orthopedic	3	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	3	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	4	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	3	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	4	0	0	0	0.0%	0.0	0.0
Burn Care	4	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	4	0	0	0	0.0%	0.0	0.0
Subacute care	4	0	0	0	0.0%	0.0	0.0
Other inpatient	4	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Numbe	r Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Tim	ne Part-Time	FTE
Administrators/Assistant Administrators	3	0	3.0	Surgical Personnel	2	0	2.0
Physicians & Dentists	0	0	0.0	Radiological Services Personnel	1	3	2.7
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	0	0	0.0
Dental Hygienists	0	0	0.0	Occupational Therapists	0	2	1.0
Registered Nurses	17	1	17.6	Occupational Therapy Assistants/Aides	0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists	2	0	2.0
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides	2	0	2.0
Ancillary Nursing Personnel	3	5	5.2	Recreational Therapists	0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists	0	0	0.0
Nurse Practitioners	0	0	0.0	Psychologists	0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers	0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals	2	0	2.0
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel	12	4	14.9
Pharmacy Personnel	2	1	2.8				
Clinical Laboratory Personnel	6	2	6.3	-	Total 52	18	61.5

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

### 130 Aspirus Stanley Hospital

Stanley, WI 54768			All GMS Ho	spitals	Analysis Are	ea	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	5A Value	Ratio	1 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$18,442,074	50.7%	48.2%	1.05	51.7%	0.98	44.4%	1.14	51.3%	0.99
Medical Assistance	\$6,665,033	18.3%	14.2%	1.29	12.2%	1.50	14.1%	1.29	18.1%	1.01
Commercial	\$8,298,440	22.8%	32.4%	0.70	31.5%	0.72	37.2%	0.61	23.8%	0.96
All Other	\$2,982,331	8.2%	5.2%	1.57	4.7%	1.76	4.3%	1.92	6.9%	1.19
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$7,894,470	21.7%	37.1%	0.59	34.8%	0.62	25.2%	0.86	24.5%	0.89
Medical Assistance	\$4,761,755	13.1%	11.2%	1.17	8.8%	1.48	10.0%	1.31	12.3%	1.07
Commercial	\$2,067,340	5.7%	14.9%	0.38	10.5%	0.54	12.1%	0.47	5.5%	1.03
Charity Care	\$211,980	0.6%	0.7%	0.80	0.4%	1.55	0.3%	1.74	0.8%	0.74
Bad Debt	\$61,149	0.2%	0.8%	0.20	1.1%	0.15	0.8%	0.20	1.6%	0.10
All Other	\$1,667,129	4.6%	3.1%	1.46	3.0%	1.50	3.5%	1.33	5.3%	0.86
Total Deductions	\$16,663,823	45.8%	67.9%	0.67	58.7%	0.78	51.9%	0.88	49.9%	0.92
Other Revenue & Net Gains of	or Losses									
Other Revenue as % of Total	al Revenue	2.7%	6.4%	0.42	4.2%	0.64	3.9%	0.68	2.6%	1.03
Net Gains/Losses as % of N	let Income	N/A	11.1%	N/A	33.8%	N/A	5.4%	N/A	0.0%	N/A
Expenses as % of Total Expe	nses									
Salary/Fringe Benefits	\$8,668,140	41.8%	41.6%	1.01	48.8%	0.86	47.1%	0.89	43.7%	0.96
Supplies & Services	\$9,873,670	47.7%	52.7%	0.91	46.5%	1.02	43.9%	1.09	47.5%	1.00
Capital Component	\$2,170,720	10.5%	5.7%	1.82	4.7%	2.24	9.0%	1.17	8.8%	1.19
Fiscal Statistics	•									
Operating Margin (%)		-2.2%	6.4%	N/A	4.9%	N/A	7.7%	N/A	-4.9%	0.45
Total Hospital Net Income (	%)	-2.2%	7.1%	N/A	7.2%	N/A	8.1%	N/A	-4.9%	0.45
Return on Equity (%)	•	-1.9%	3.1%	N/A	1.3%	N/A	8.5%	N/A	-3.7%	0.50
Current Ratio		1.5	2.9	0.53	1.1	1.34	2.4	0.63	3.5	0.43
Days in Net Patient Account	ts Receivable	54.7	85.9	0.64	210.1	0.26	60.0	0.91	51.5	1.06
Average Payment Period		42.8	125.5	0.34	460.7	0.09	45.4	0.94	17.4	2.46
Equity Financing (%)		17.4%	57.8%	0.30	38.6%	0.45	37.9%	0.46	21.8%	0.80
Long-Term Debt to Equity R	atio	4.2	0.4	10.71	0.9	4.58	1.0	4.07	3.4	1.24
Times Interest Earned		0.1	12.0	0.01	22.9	0.01	7.3	0.02	-1.5	N/A
Total Asset Turnover		0.8	0.4	1.98	0.2	4.78	1.0	0.81	8.0	1.12
Average Age of Plant (Years	s)	1.5	19.6	0.08	56.0	0.03	5.6	0.27	0.9	1.57
Increase (Decrease) Total N	let Patient Revenue	23.4%	3.9%	5.93	7.4%	3.16	7.6%	3.10	10.1%	2.31
Outpatient Gross Revenue	(% of Total GPR)	85.5%	67.6%	1.27	76.6%	1.12	83.4%	1.03	86.1%	0.99
Net Revenue Statistics										
Inpatient Net Revenue per I	Discharge	\$13,581	\$19,469	0.70	\$17,024	0.80	\$20,257	0.67	\$11,778	1.15
Inpatient Net Revenue per I	Day	\$2,044	\$3,859	0.53	\$3,633	0.56	\$3,306	0.62	\$1,968	1.04
Outpatient Net Revenue per	r Visit	\$1,047	\$875	1.20	\$979	1.07	\$992	1.05	\$866	1.21
Income Stat	ement		As	sets		:	Liabili	ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$36,387,880	Cash & Ca	sh Equivalents		\$114,730	Curre	ent Liabilities		\$2	2,262,197
Less Deductions	\$16,663,823		Receivables		\$2,953,791	Long-	-Term Debt			,428,953
Net Patient Revenue	\$19,724,057	Other Rece			\$5,825		· Liabilities		•	\$52,128
Plus Other Revenue	\$539,894				, - , - = -		ototal		\$19	9,743,278
Total Revenue	\$20,263,952	Land, Build	lings & Equipmer	nt (Net)	\$20,431,334				, ,	. , -
Less Expenses	\$20,712,530	Other Asse		` '	\$394,546	Unres	stricted Fund Ba	lance	\$4	1,156,950
Non-Operating Gains/Losses	\$5				, ,		icted Fund Bala		*	\$0
Net Income	-\$448,573	Total Asset	S		\$23,900,226		Liabilities & Fun		\$23	3,900,228
	Ţ <b>, 3</b>				, -,,==•				7-0	, ,

### 324 Aspirus Plover Hospital

5409 Vern Holmes Dr Stevens Point, WI 54482

715-344-1600

Fiscal Year: Type:

Control:

07/01 to 06/30

GMS

General Medical & Surgical Other Not-For-Profit

Analysis Area:

County:

Portage North Central (6)

Volume Group:

		All GMS Ho	ospitals	Analysis <i>i</i>	Area	Volume G	roup	FY 2023 v	s. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	16.2%	61.5%	0.26	56.9%	0.28	13.7%	1.18	63.9%	0.25
Obstetrics	0.0%	41.1%	N/A	33.7%	N/A	0.0%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	64.1%	N/A	95.3%	N/A	0.0%	N/A
Total Hospital	16.2%	61.6%	0.26	51.1%	0.32	19.0%	0.85	63.9%	0.25
Average Census (Patients)									
Adult Medical-Surgical	1.3	24.9	0.05	14.9	0.09	1.7	0.77	5.1	0.25
Obstetrics	0.0	5.0	N/A	3.0	N/A	0.0	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	2.6	N/A	0.3	N/A	0.0	N/A
Total Hospital	1.3	44.9	0.03	28.6	0.05	2.5	0.52	5.1	0.25
Average Length of Stay (Days)									
Adult Medical-Surgical	3.4	4.5	0.75	4.7	0.74	3.5	0.99	5.4	0.64
Obstetrics	0.0	2.4	N/A	2.4	N/A	0.0	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	4.1	N/A	3.2	N/A	0.0	N/A
Total Hospital	3.4	4.9	0.69	4.1	0.81	4.4	0.76	5.4	0.62
Surgical Operations									
Inpatient	4	989	0.00	1,050	0.00	63	0.06	18	0.22
Outpatient	766	4,208	0.18	4,075	0.19	1,640	0.47	1,325	0.58
Inpatient as % of All Surgeries	0.5%	19.0%	0.03	20.5%	0.03	3.7%	0.14	1.3%	0.39
Outpatient Visits									
Non-Emergency Visits	6,860	131,799	0.05	89,194	0.08	15,186	0.45	15,256	0.45
Emergency Visits	8,993	16,822	0.53	12,167	0.74	3,910	2.30	9,433	0.95
Full-Time Equivalents (FTEs)									
Administrators	1.0	17.5	0.06	21.2	0.05	1.9	0.53	5.3	0.19
Nurses, Licensed	43.9	232.9	0.19	219.5	0.20	31.3	1.40	49.8	0.88
Ancillary Nursing Personnel	6.8	42.6	0.16	62.9	0.11	6.3	1.07	37.4	0.18
All Other Personnel	63.5	453.0	0.14	424.5	0.15	60.7	1.05	18.3	3.48
Total FTEs	115.2	746.0	0.15	728.1	0.16	100.2	1.15	110.7	1.04
FTEs per 100 Patient Census (Adjusted)									
Administrators	4.8	12.3	0.39	16.3	0.29	12.8	0.37	13.2	0.36
Nurses, Licensed	209.6	163.8	1.28	168.3	1.25	213.7	0.98	125.0	1.68
Ancillary Nursing Personnel	32.2	30.0	1.08	48.2	0.67	43.1	0.75	93.8	0.34
All Other Personnel	303.1	318.6	0.95	325.5	0.93	414.9	0.73	45.8	6.61
Total FTEs	549.7	524.6	1.05	558.3	0.98	684.6	0.80	277.9	1.98
Total Hospital:	Contract with:			care-certified Sv				Nursery:	
Beds Set Up & Staffed 8	Health Maintenance	Э ,,	Α	verage Beds Us	ed	0	Bassi	nets	0

lotal Hospital:	
Beds Set Up & Staffed	8
Discharges	141
Inpatient Days	473

Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

Yes Yes Average Beds Used Discharges Inpatient Days

0 **Total Births** 0 0 Newborn Days 0

## **324 Aspirus Plover Hospital** Stevens Point, WI 54482

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	8	138	473	16.2%	1.3	3.4
Orthopedic	3	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	3	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	3	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	4	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	3	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	4	0	0	0	0.0%	0.0	0.0
Burn Care	4	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	4	0	0	0	0.0%	0.0	0.0
Subacute care	4	0	0	0	0.0%	0.0	0.0
Other inpatient	4	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	1	0	1.0	Surgical Personnel		0	3	3.8
Physicians & Dentists	7	1	8.3	Radiological Services Personnel		3	5	9.3
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		0	0	0.0
Dental Hygienists	0	0	0.0	Occupational Therapists		0	0	0.0
Registered Nurses	13	21	36.2	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		0	0	0.0
Licensed Practical Nurses	1	1	2.0	Physical Therapy Assistants/Aides		0	0	0.0
Ancillary Nursing Personnel	2	5	6.8	Recreational Therapists		0	0	0.0
Physician Assistants	3	3	6.8	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	4	2	5.8	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		0	0	0.0
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		6	8	16.0
Pharmacy Personnel	0	0	0.0					
Clinical Laboratory Personnel	0	0	0.0		Total	52	55	115.2

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

## 324 Aspirus Plover Hospital

Stevens Point, WI 54482			All GMS Hospitals		Analysis Area		Volume Group		FY 2023 vs. 2022	
Selected Financial Statistics		FY 2023	Value	Ratio	6 Value	Ratio	1 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	<b>Gross Patient Revenue</b>									
Medicare	\$23,994,448	36.9%	48.2%	0.76	51.9%	0.71	44.4%	0.83	44.5%	0.83
Medical Assistance	\$11,395,457	17.5%	14.2%	1.23	13.6%	1.29	14.1%	1.24	13.9%	1.26
Commercial	\$25,147,093	38.6%	32.4%	1.19	28.8%	1.34	37.2%	1.04	35.3%	1.09
All Other	\$4,555,922	7.0%	5.2%	1.34	5.7%	1.22	4.3%	1.64	6.3%	1.12
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$18,010,510	27.7%	37.1%	0.75	38.3%	0.72	25.2%	1.10	29.4%	0.94
Medical Assistance	\$10,692,128	16.4%	11.2%	1.47	10.8%	1.52	10.0%	1.64	12.6%	1.30
Commercial	\$10,033,775	15.4%	14.9%	1.03	10.2%	1.52	12.1%	1.28	15.4%	1.00
Charity Care	\$2,001	0.0%	0.7%	0.00	0.5%	0.01	0.3%	0.01	0.5%	0.01
Bad Debt	\$2,100	0.0%	0.8%	0.00	0.7%	0.00	0.8%	0.00	0.2%	0.02
All Other	\$3,347,695	5.1%	3.1%	1.64	3.7%	1.38	3.5%	1.49	2.9%	1.79
Total Deductions	\$42,088,209	64.7%	67.9%	0.95	64.1%	1.01	51.9%	1.25	61.0%	1.06
Other Revenue & Net Gains	•									
Other Revenue as % of Tot		1.2%	6.4%	0.18	3.3%	0.35	3.9%	0.30	0.9%	1.23
Net Gains/Losses as % of N	Net Income	0.0%	11.1%	N/A	43.0%	N/A	5.4%	N/A	0.0%	N/A
Expenses as % of Total Expe	nses									
Salary/Fringe Benefits	\$4,269,504	24.0%	41.6%	0.58	38.8%	0.62	47.1%	0.51	35.0%	0.69
Supplies & Services	\$11,642,974	65.6%	52.7%	1.24	56.2%	1.17	43.9%	1.49	56.4%	1.16
Capital Component	\$1,844,391	10.4%	5.7%	1.81	4.9%	2.11	9.0%	1.16	8.6%	1.21
Fiscal Statistics										
Operating Margin (%)		23.7%	6.4%	3.72	1.4%	16.59	7.7%	3.06	22.1%	1.07
Total Hospital Net Income (	%)	23.7%	7.1%	3.34	2.5%	9.55	8.1%	2.91	22.1%	1.07
Return on Equity (%)		0.0%	3.1%	N/A	0.6%	N/A	8.5%	N/A	0.0%	N/A
Current Ratio		0.0	2.9	N/A	1.0	N/A	2.4	N/A	0.0	N/A
Days in Net Patient Accoun	ts Receivable	0.0	85.9	N/A	174.2	N/A	60.0	N/A	0.0	N/A
Average Payment Period		0.0	125.5	N/A	378.0	N/A	45.4	N/A	0.0	N/A
Equity Financing (%)		0.0%	57.8%	N/A	34.7%	N/A	37.9%	N/A	0.0%	N/A
Long-Term Debt to Equity F	Ratio	0.0	0.4	N/A	1.1	N/A	1.0	N/A	0.0	N/A
Times Interest Earned		0.0	12.0	N/A	5.7	N/A	7.3	N/A	0.0	N/A
Total Asset Turnover		0.0	0.4	N/A	0.2	N/A	1.0	N/A	0.0	N/A
Average Age of Plant (Year	s)	0.0	19.6	N/A	39.8	N/A	5.6	N/A	0.0	N/A
Increase (Decrease) Total N	Net Patient Revenue	-28.1%	3.9%	N/A	3.0%	N/A	7.6%	N/A	-13.2%	2.13
Outpatient Gross Revenue	(% of Total GPR)	90.4%	67.6%	1.34	73.4%	1.23	83.4%	1.08	89.0%	1.02
Net Revenue Statistics										
Inpatient Net Revenue per l	Discharge	\$10,762	\$19,469	0.55	\$16,243	0.66	\$20,257	0.53	\$7,723	1.39
Inpatient Net Revenue per l	Day	\$2,073	\$3,859	0.54	\$3,215	0.64	\$3,306	0.63	\$1,661	1.25
Outpatient Net Revenue pe	r Visit	\$1,356	\$875	1.55	\$1,234	1.10	\$992	1.37	\$1,194	1.14
Income Statement			As	sets		- :	Liabili	ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$65,092,918	Cash & Ca	sh Equivalents		9	\$0   Curre	nt Liabilities			\$0
Less Deductions	\$42,088,209		t Receivables		Ç	\$0 Long-	Term Debt			\$0
Net Patient Revenue	\$23,004,709	Other Rece				\$0 Other Liabilities				\$0
Plus Other Revenue	\$270,655	:					total			\$0
Total Revenue	\$23,275,366	Land, Build	dings & Equipmer	nt (Net)	9	\$0				
Less Expenses	\$17,756,869	Other Asse		` '			tricted Fund Ba	lance		\$0
Non-Operating Gains/Losses	\$0					Restricted Fund Balance				\$0
Net Income	\$5,518,497	Total Asset	s		9	\$0 Total I	Liabilities & Fun	d Balance		\$0
	, , , , , , , , , , , , , , , , , , , ,									7 -

### 131 Aspirus Stevens Point Hospital

2,696

11,066

900 Illinois Avenue Stevens Point, WI 54481

Discharges

Inpatient Days

Fiscal Year: 07/01 to 06/30 Type:

GMS

General Medical & Surgical

County: Analysis Area: Portage North Central (6)

**Total Births** 

Newborn Days

0

0

299

579

Volume Group:

Otovolis i sint, vvi stato i				criciai Mcalcai e	Ū	volunic O	ioup. o		
715-346-5000		Contr	ol: O	ther Not-For-Pro	ofit				
		All GMS Ho	ospitals	Analysis Area		Volume Group		FY 2023 vs. 2022	
			'	6		6	.		
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	36.1%	61.5%	0.59	56.9%	0.63	62.5%	0.58	25.8%	1.40
Obstetrics	14.5%	41.1%	0.35	33.7%	0.06	35.5%	0.41	14.3%	1.01
Pediatrics	0.0%	67.0%	N/A	64.1%	N/A	90.3%	N/A	0.0%	N/A
Total Hospital	33.0%	61.6%	0.53	51.1%	0.65	61.3%	0.54	39.5%	0.83
Average Census (Patients)									
Adult Medical-Surgical	13.4	24.9	0.54	14.9	0.90	27.9	0.48	10.8	1.24
Obstetrics	2.0	5.0	0.41	3.0	0.67	4.2	0.48	2.0	1.01
Pediatrics	0.0	1.7	N/A	2.6	N/A	3.6	N/A	0.0	N/A
Total Hospital	30.3	44.9	0.68	28.6	1.06	54.3	0.56	29.6	1.02
Average Length of Stay (Days)									
Adult Medical-Surgical	4.3	4.5	0.94	4.7	0.92	4.4	0.96	4.4	0.97
Obstetrics	2.1	2.4	0.85	2.4	0.87	2.4	0.86	2.0	1.01
Pediatrics	0.0	3.8	N/A	4.1	N/A	3.4	N/A	0.0	N/A
Total Hospital	4.1	4.9	0.85	4.1	0.99	4.7	0.87	4.3	0.96
Surgical Operations									
Inpatient	493	989	0.50	1,050	0.47	1,120	0.44	550	0.90
Outpatient	5,133	4,208	1.22	4,075	1.26	5,321	0.96	4,733	1.08
Inpatient as % of All Surgeries	8.8%	19.0%	0.46	20.5%	0.43	17.4%	0.50	10.4%	0.84
Outpatient Visits									
Non-Emergency Visits	99,683	131,799	0.76	89,194	1.12	201,183	0.50	84,468	1.18
Emergency Visits	14,818	16,822	0.88	12,167	1.22	23,507	0.63	25,535	0.58
Full-Time Equivalents (FTEs)									
Administrators	22.0	17.5	1.26	21.2	1.04	18.1	1.21	33.9	0.65
Nurses, Licensed	120.7	232.9	0.52	219.5	0.55	312.2	0.39	127.8	0.94
Ancillary Nursing Personnel	32.7	42.6	0.77	62.9	0.52	44.9	0.73	57.2	0.57
All Other Personnel	260.3	453.0	0.57	424.5	0.61	592.5	0.44	255.2	1.02
Total FTEs	435.6	746.0	0.58	728.1	0.60	967.7	0.45	474.0	0.92
FTEs per 100 Patient Census (Adjusted)									
Administrators	14.1	12.3	1.15	16.3	0.87	9.7	1.45	22.0	0.64
Nurses, Licensed	77.4	163.8	0.47	168.3	0.46	167.7	0.46	83.0	0.93
Ancillary Nursing Personnel	20.9	30.0	0.70	48.2	0.43	24.1	0.87	37.2	0.56
All Other Personnel	166.8	318.6	0.52	325.5	0.51	318.3	0.52	165.7	1.01
Total FTEs	279.1	524.6	0.53	558.3	0.50	519.9	0.54	307.9	0.91
Total Hospital:	Contract with:		Medic	care-certified S	wina Beds:		Newborn	Nurserv:	
Beds Set Up & Staffed 92	Health Maintenance			Average Beds Used			Bassin		14
Disable and a control of the control		V		:!		0	T-4-1 D		000

Yes

Yes

Organization (HMO)

Organization (PPO)

Preferred Provider

Discharges

Inpatient Days

# **131 Aspirus Stevens Point Hospital** Stevens Point, WI 54481

		Beds Set Up				Average	Average	
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay	
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)	
General Medical-Surgical								
Adult Medical-Surgical, Acute	1	37	1,144	4,879	36.1%	13.4	4.3	
Orthopedic	2	0	0	0	0.0%	0.0	0.0	
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0	
Hospice	2	0	0	0	0.0%	0.0	0.0	
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0	
Other Acute	3	0	0	0	0.0%	0.0	0.0	
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0	
Obstetrics	1	14	360	741	14.5%	2.0	2.1	
Psychiatric	1	14	441	1,153	22.6%	3.2	2.6	
Alcoholism/chemical dependency	2	0	0	0	0.0%	0.0	0.0	
ICU/CCU								
Medical-Surgical Intensive Care	3	27	751	4,293	43.6%	11.8	5.7	
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0	
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0	
Burn Care	5	0	0	0	0.0%	0.0	0.0	
Mixed Intensive Care	2	0	0	0	0.0%	0.0	0.0	
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0	
Neonatal Intensive/Intermediate Care	2	0	0	0	0.0%	0.0	0.0	
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0	
Subacute care	5	0	0	0	0.0%	0.0	0.0	
Other inpatient	3	0	0	0	0.0%	0.0	0.0	

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	22	0	22.0	Surgical Personnel	7	5	10.9
Physicians & Dentists	0	0	0.0	Radiological Services Personnel	17	3	20.2
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	6	7	11.3
Dental Hygienists	0	0	0.0	Occupational Therapists	4	2	6.1
Registered Nurses	86	49	120.7	Occupational Therapy Assistants/Aides	2	0	2.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists	9	11	15.0
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides	1	1	2.0
Ancillary Nursing Personnel	16	37	32.7	Recreational Therapists	0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists	2	1	3.1
Nurse Practitioners	0	0	0.0	Psychologists	1	0	1.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers	0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals	57	24	72.3
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel	60	36	77.9
Pharmacy Personnel	7	5	9.0				
Clinical Laboratory Personnel	19	6	24.3	1	Total 318	192	435.6

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

## 131 Aspirus Stevens Point Hospital

Stevens Point, WI 54481			All GMS Hos	spitals	Analysis Area		Volume Group		FY 2023 vs. 2022	
Selected Financial Statistics		FY 2023	Value	Ratio	6 Value	Ratio	6 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$205,037,236	49.1%	48.2%	1.02	51.9%	0.95	44.9%	1.09	48.6%	1.01
Medical Assistance	\$62,234,034	14.9%	14.2%	1.05	13.6%	1.10	18.0%	0.83	15.4%	0.97
Commercial	\$128,684,244	30.8%	32.4%	0.95	28.8%	1.07	32.5%	0.95	30.8%	1.00
All Other	\$21,303,945	5.1%	5.2%	0.98	5.7%	0.89	4.6%	1.12	5.3%	0.96
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$158,394,352	38.0%	37.1%	1.02	38.3%	0.99	35.8%	1.06	34.9%	1.09
Medical Assistance	\$51,649,829	12.4%	11.2%	1.11	10.8%	1.15	14.0%	0.88	11.9%	1.04
Commercial	\$40,950,843	9.8%	14.9%	0.66	10.2%	0.97	13.9%	0.71	9.1%	1.08
Charity Care	\$2,711,018	0.6%	0.7%	0.89	0.5%	1.35	0.5%	1.22	0.7%	0.87
Bad Debt	\$1,043,525	0.3%	0.8%	0.30	0.7%	0.37	0.8%	0.30	0.8%	0.31
All Other	\$19,576,605	4.7%	3.1%	1.50	3.7%	1.26	2.9%	1.63	4.2%	1.11
Total Deductions	\$274,326,171	65.7%	67.9%	0.97	64.1%	1.03	67.9%	0.97	61.7%	1.07
Other Revenue & Net Gains of										
Other Revenue as % of Tota		1.2%	6.4%	0.18	3.3%	0.35	6.1%	0.19	5.1%	0.23
Net Gains/Losses as % of N	let Income	0.0%	11.1%	0.00	43.0%	0.00	10.0%	0.00	N/A	N/A
Expenses as % of Total Expe	nses									
Salary/Fringe Benefits	\$55,515,844	38.7%	41.6%	0.93	38.8%	1.00	43.9%	0.88	40.9%	0.95
Supplies & Services	\$75,664,715	52.8%	52.7%	1.00	56.2%	0.94	49.1%	1.07	52.6%	1.00
Capital Component	\$12,122,077	8.5%	5.7%	1.47	4.9%	1.72	6.9%	1.22	6.5%	1.31
Fiscal Statistics										
Operating Margin (%)		0.9%	6.4%	0.14	1.4%	0.63	7.1%	0.13	-4.7%	N/A
Total Hospital Net Income (9	%)	0.9%	7.1%	0.13	2.5%	0.36	7.8%	0.12	-4.7%	N/A
Return on Equity (%)		1.4%	3.1%	0.45	0.6%	2.50	2.1%	0.66	-7.1%	N/A
Current Ratio		3.5	2.9	1.22	1.0	3.36	2.2	1.59	2.9	1.23
Days in Net Patient Account	s Receivable	54.7	85.9	0.64	174.2	0.31	119.9	0.46	56.3	0.97
Average Payment Period		19.8	125.5	0.16	378.0	0.05	229.7	0.09	22.9	0.86
Equity Financing (%)		34.5%	57.8%	0.60	34.7%	0.99	53.3%	0.65	36.3%	0.95
Long-Term Debt to Equity R	atio	1.7	0.4	4.24	1.1	1.46	0.5	3.40	1.5	1.14
Times Interest Earned		1.8	12.0	0.15	5.7	0.32	9.1	0.20	-5.4	N/A
Total Asset Turnover		1.5	0.4	3.59	0.2	6.95	0.3	5.76	1.5	1.01
Average Age of Plant (Years	s)	1.4	19.6	0.07	39.8	0.04	25.3	0.06	0.9	1.69
Increase (Decrease) Total N		-2.1%	3.9%	N/A	3.0%	N/A	4.1%	N/A	16.5%	N/A
Outpatient Gross Revenue (		80.6%	67.6%	1.19	73.4%	1.10	71.5%	1.13	80.8%	1.00
Net Revenue Statistics										
Inpatient Net Revenue per [	Discharge	\$8,430	\$19,469	0.43	\$16,243	0.52	\$18,306	0.46	\$9,820	0.86
Inpatient Net Revenue per D		\$2,054	\$3,859	0.53	\$3,215	0.64	\$3,976	0.52	\$2,288	0.90
Outpatient Net Revenue per	-	\$1,059	\$875	1.21	\$1,234	0.86	\$752	1.41	\$1,131	0.94
Income Stat			•	sets	* / -	1			d Balances	
Gross Patient Revenue (GPR)	\$417,259,459	Cash & Ca	sh Equivalents		\$606,290	Curre	nt Liabilities			,230,244
Less Deductions	\$274,326,171	Net Patient Receivables			\$21,437,668	Long-Term Debt				3,926,814
Net Patient Revenue	\$142,933,288	Other Receivables			\$201,046	. •			\$546,536	
Plus Other Revenue	\$1,674,739	Culci Necelvables		Ţ <u>_</u>	Subtotal			\$61,703,594		
Total Revenue	\$144,608,027	Land. Build	lings & Equipmen	nt (Net)	\$68,682,385				ψ01,100,094	
Less Expenses	\$143,302,636	Other Asse		( )	\$3,243,989	Unres	stricted Fund Ba	\$32	2,467,784	
Non-Operating Gains/Losses	\$3		· <del></del>		Ţ5, <u>2</u> 15,556	Restricted Fund Balance			<b>402</b>	\$0
Net Income	\$1,305,394	Total Asset	s		\$94,171,378		Liabilities & Fun		\$94	,171,378
1,51,111001110	ψ1,000,004	10101710301	.0		ψο 1, 17 1,070	· Iotal	LIGDINGOO Q I UII	a Dalarioc	ψυπ	, ,

## 335 Marshfield Medical Center-River Region at Stevens Point

1400 State Highway 66 Stevens Point, WI 54481

Inpatient Days

575

Preferred Provider

Organization (PPO)

715-997-6000

Fiscal Year: Type:

01/01 to 12/31 GMS

Inpatient Days

General Medical & Surgical

County: Analysis Area: Portage North Central (6)

0

Newborn Days

0

Volume Group:

Control:	Other Not-For-Profit

		All GMS Ho	spitals	Analysis <i>i</i> 6	Area	Volume G 3	roup	FY 2023	VS.
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	31.5%	61.5%	0.51	56.9%	0.55	32.8%	0.96	0.0%	N/A
Obstetrics	0.0%	41.1%	N/A	33.7%	N/A	18.9%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	64.1%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	31.5%	61.6%	0.51	51.1%	0.62	35.7%	0.88	0.0%	N/A
Average Census (Patients)									
Adult Medical-Surgical	1.6	24.9	0.06	14.9	0.11	5.6	0.28	0.0	N/A
Obstetrics	0.0	5.0	N/A	3.0	N/A	8.0	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	2.6	N/A	0.0	N/A	0.0	N/A
Total Hospital	1.6	44.9	0.04	28.6	0.06	8.1	0.20	0.0	N/A
Average Length of Stay (Days)	1								
Adult Medical-Surgical	2.9	4.5	0.64	4.7	0.63	3.8	0.77	0.0	N/A
Obstetrics	0.0	2.4	N/A	2.4	N/A	2.1	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	4.1	N/A	0.0	N/A	0.0	N/A
Total Hospital	2.9	4.9	0.60	4.1	0.70	3.8	0.77	0.0	N/A
Surgical Operations									
Inpatient	2	989	0.00	1,050	0.00	135	0.01	0	N/A
Outpatient	987	4,208	0.23	4,075	0.24	1,616	0.61	0	N/A
Inpatient as % of All Surgeries	0.2%	19.0%	0.01	20.5%	0.01	7.7%	0.03	0.0%	N/A
Outpatient Visits									
Non-Emergency Visits	58,458	131,799	0.44	89,194	0.66	55,406	1.06	0	N/A
Emergency Visits	3,913	16,822	0.23	12,167	0.32	8,784	0.45	0	N/A
Full-Time Equivalents (FTEs)									
Administrators	0.0	17.5	N/A	21.2	N/A	10.8	N/A	0.0	N/A
Nurses, Licensed	43.5	232.9	0.19	219.5	0.20	65.3	0.67	0.0	N/A
Ancillary Nursing Personnel	0.0	42.6	N/A	62.9	N/A	8.4	N/A	0.0	N/A
All Other Personnel	117.9	453.0	0.26	424.5	0.28	151.7	0.78	0.0	N/A
Total FTEs	161.4	746.0	0.22	728.1	0.22	236.3	0.68	0.0	N/A
FTEs per 100 Patient Census (Adjusted)					[				
Administrators	0.0	12.3	N/A	16.3	N/A	21.5	N/A	0.0	N/A
Nurses, Licensed	94.3	163.8	0.58	168.3	0.56	129.7	0.73	0.0	N/A
Ancillary Nursing Personnel	0.0	30.0	N/A	48.2	N/A	16.8	N/A	0.0	N/A
All Other Personnel	255.5	318.6	0.80	325.5	0.78	301.4	0.85	0.0	N/A
Total FTEs	349.9	524.6	0.67	558.3	0.63	469.3	0.75	0.0	N/A
Total Hospital:	Contract with:			care-certified Sv			Newborn N		
Beds Set Up & Staffed 5	Health Maintenance	、 Yes		verage Beds Us	ed	0	Bassine		0
Discharges 197	Organization (HMO	) res	D	ischarges		0	Total Bi	rths	0
D						^	NI I	_	_

Yes

# 335 Marshfield Medical Center-River Region at Stevens Point

Stevens Point, WI 54481

,		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	5	197	575	31.5%	1.6	2.9
Orthopedic	3	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	3	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency		0		0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	3	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	F	-ull-Time	Part-Time	FTE
Administrators/Assistant Administrators	0	0	0.0	Surgical Personnel		3	2	3.1
Physicians & Dentists	14	22	17.4	Radiological Services Personnel		11	0	11.0
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		0	0	0.0
Dental Hygienists	0	0	0.0	Occupational Therapists		1	4	1.0
Registered Nurses	25	27	36.0	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		2	1	2.8
Licensed Practical Nurses	2	0	2.0	Physical Therapy Assistants/Aides		0	0	0.0
Ancillary Nursing Personnel	0	0	0.0	Recreational Therapists		0	0	0.0
Physician Assistants	0	1	0.8	Dietitians & Nutritionists		0	1	0.8
Nurse Practitioners	2	1	3.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	1	2	2.5	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		35	18	42.5
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		14	0	14.0
Pharmacy Personnel	1	0	1.0					
Clinical Laboratory Personnel	11	1	11.2		Total	132	84	161.4

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 335 Marshfield Medical Center-River Region at Stevens Point

Stevens Point, WI 54481			All GMS Ho	spitals	Analysis Are	ea	Volume G	roup	FY 2023	3 vs.
Selected Financial Statistics		FY 2023	Value	Ratio	6 Value	Ratio	3 Value	Ratio	FY	Ratio
Gross Revenue as % of Total G	ross Patient Revenue									
Medicare	\$68,077,001	57.5%	48.2%	1.19	51.9%	1.11	50.4%	1.14	0.0%	N/A
Medical Assistance	\$8,375,790	7.1%	14.2%	0.50	13.6%	0.52	11.9%	0.59	0.0%	N/A
Commercial	\$38,435,129	32.4%	32.4%	1.00	28.8%	1.13	34.9%	0.93	0.0%	N/A
All Other	\$3,587,875	3.0%	5.2%	0.58	5.7%	0.53	2.7%	1.10	0.0%	N/A
<b>Deductions as % of Total Gross</b>	Patient Revenue									
Medicare	\$48,217,100	40.7%	37.1%	1.10	38.3%	1.06	34.8%	1.17	0.0%	N/A
Medical Assistance	\$8,076,698	6.8%	11.2%	0.61	10.8%	0.63	8.4%	0.81	0.0%	N/A
Commercial	\$12,016,082	10.1%	14.9%	0.68	10.2%	1.00	13.4%	0.76	0.0%	N/A
Charity Care	\$111,335	0.1%	0.7%	0.13	0.5%	0.20	0.7%	0.14	0.0%	N/A
Bad Debt	\$2,155,588	1.8%	0.8%	2.15	0.7%	2.72	1.0%	1.90	0.0%	N/A
All Other	\$2,384,148	2.0%	3.1%	0.64	3.7%	0.54	1.9%	1.09	0.0%	N/A
Total Deductions	\$72,960,951	61.6%	67.9%	0.91	64.1%	0.96	60.1%	1.03	0.0%	N/A
Other Revenue & Net Gains or I										
Other Revenue as % of Total F		0.1%	6.4%	0.01	3.3%	0.02	3.7%	0.02	0.0%	N/A
Net Gains/Losses as % of Net		0.0%	11.1%	N/A	43.0%	N/A	21.8%	N/A	0.0%	N/A
Expenses as % of Total Expens	es									
Salary/Fringe Benefits	\$16,382,372	32.2%	41.6%	0.77	38.8%	0.83	46.1%	0.70	0.0%	N/A
Supplies & Services	\$31,791,360	62.5%	52.7%	1.19	56.2%	1.11	46.6%	1.34	0.0%	N/A
Capital Component	\$2,663,402	5.2%	5.7%	0.91	4.9%	1.07	7.3%	0.72	0.0%	N/A
Fiscal Statistics										
Operating Margin (%)		-11.6%	6.4%	N/A	1.4%	N/A	8.5%	N/A	0.0%	N/A
Total Hospital Net Income (%)		-11.6%	7.1%	N/A	2.5%	N/A	10.7%	N/A	0.0%	N/A
Return on Equity (%)		-0.2%	3.1%	N/A	0.6%	N/A	2.9%	N/A	0.0%	N/A
Current Ratio		0.9	2.9	0.31	1.0	0.86	1.7	0.52	0.0	N/A
Days in Net Patient Accounts I	Receivable	2,170.3	85.9	25.26	174.2	12.46	136.5	15.89	0.0	N/A
Average Payment Period		5,124.3	125.5	40.83	378.0	13.56	286.0	17.92	0.0	N/A
Equity Financing (%)		31.3%	57.8%	0.54	34.7%	0.90	49.5%	0.63	0.0%	N/A
Long-Term Debt to Equity Rati	0	1.3	0.4	3.31	1.1	1.14	0.6	2.07	0.0	N/A
Times Interest Earned		0.0	12.0	N/A	5.7	N/A	15.7	N/A	0.0	N/A
Total Asset Turnover		0.0	0.4	0.04	0.2	0.07	0.3	0.06	0.0	N/A
Average Age of Plant (Years)		370.0	19.6	18.91	39.8	9.28	26.1	14.19	0.0	N/A
Increase (Decrease) Total Net	Patient Revenue	0.0%	3.9%	N/A	3.0%	N/A	9.7%	N/A	0.0%	N/A
Outpatient Gross Revenue (%		96.6%	67.6%	1.43	73.4%	1.31	84.3%	1.15	N/A	N/A
Net Revenue Statistics										
Inpatient Net Revenue per Dis	charge	\$12,082	\$19,469	0.62	\$16,243	0.74	\$14,823	0.82	\$0	N/A
Inpatient Net Revenue per Day		\$4,104	\$3,859	1.06	\$3,215	1.28	\$3,524	1.16	\$0	N/A
Outpatient Net Revenue per V		\$726	\$875	0.83	\$1,234	0.59	\$832	0.87	\$0	N/A
Income Staten		;		sets	Ψ1,201	;	•	-	d Balances	14// (
Gross Patient Revenue (GPR)	\$118,475,795	Cach & Ca	sh Equivalents	55612	-\$12,808,371	Curre	ent Liabilities	ties & Full		5,370,414
Less Deductions	\$72,960,951		: Receivables		\$270,627,028	•	-Term Debt			2,290,701
Net Patient Revenue	\$45,514,844	Other Rece			\$219,577,908		Liabilities			
Plus Other Revenue		Other Rece	eivables		φ219,3 <i>11</i> ,900					,289,257
Total Revenue	\$35,856 \$45,550,700	Land Ruile	lings & Equipmer	nt (Not)	\$1,113,004,986	Suk	ototal		ֆ1,9/9	9,950,372
			•	it (INCL)		Llore	stricted Fund Ba	lanco	<sub>ф</sub>	2 727 111
Less Expenses	\$50,837,134	Other Asse	19		\$1,293,275,930					3,727,111
Non-Operating Gains/Losses	\$0 \$5,396,434	Total Asset	•		¢2 002 677 404		icted Fund Bala			5,027,856
Net Income	-\$5,286,434	Total Asset	S		\$2,883,677,481	iotal	Liabilities & Fun	iu Baiance	\$2,883	3,677,483

## 132 Stoughton Hospital Association

900 Ridge Street Stoughton, WI 53589 608-873-6611

Discharges

Inpatient Days

675

3,632

Fiscal Year: Type:

Control:

10/01 to 09/30 GMS

Other Not-For-Profit

County: Analysis Area: Critical Access Hospital

20

204

**Total Births** 

Newborn Days

0

0

Dane Southern (1)

Volume Group: 3

		All GMS Ho	ospitals	Analysis 1	Area	Volume G 3	iroup	FY 2023 v	s. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	32.2%	61.5%	0.52	59.9%	0.54	32.8%	0.98	32.0%	1.01
Obstetrics	0.0%	41.1%	N/A	39.5%	N/A	18.9%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	66.9%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	35.5%	61.6%	0.58	61.8%	0.58	35.7%	1.00	33.3%	1.07
Average Census (Patients)									
Adult Medical-Surgical	5.2	24.9	0.21	26.8	0.19	5.6	0.92	5.4	0.95
Obstetrics	0.0	5.0	N/A	4.5	N/A	8.0	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	2.8	N/A	0.0	N/A	0.0	N/A
Total Hospital	10.0	44.9	0.22	55.6	0.18	8.1	1.24	9.7	1.03
Average Length of Stay (Days)									
Adult Medical-Surgical	3.1	4.5	0.68	4.5	0.69	3.8	0.82	3.6	0.85
Obstetrics	0.0	2.4	N/A	2.6	N/A	2.1	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	4.6	N/A	0.0	N/A	0.0	N/A
Total Hospital	5.4	4.9	1.11	5.1	1.06	3.8	1.41	6.0	0.89
Surgical Operations									
Inpatient	67	989	0.07	948	0.07	135	0.50	77	0.87
Outpatient	1,181	4,208	0.28	4,423	0.27	1,616	0.73	971	1.22
Inpatient as % of All Surgeries	5.4%	19.0%	0.28	17.6%	0.30	7.7%	0.70	7.3%	0.73
Outpatient Visits									
Non-Emergency Visits	76,461	131,799	0.58	185,542	0.41	55,406	1.38	71,381	1.07
Emergency Visits	6,930	16,822	0.41	18,373	0.38	8,784	0.79	6,168	1.12
Full-Time Equivalents (FTEs)									
Administrators	22.0	17.5	1.26	18.2	1.21	10.8	2.03	22.0	1.00
Nurses, Licensed	67.2	232.9	0.29	281.6	0.24	65.3	1.03	57.8	1.16
Ancillary Nursing Personnel	5.7	42.6	0.13	39.5	0.14	8.4	0.68	7.3	0.78
All Other Personnel	162.1	453.0	0.36	649.6	0.25	151.7	1.07	152.7	1.06
Total FTEs	257.0	746.0	0.34	989.0	0.26	236.3	1.09	239.8	1.07
FTEs per 100 Patient Census (Adjusted)									
Administrators	23.2	12.3	1.88	11.4	2.03	21.5	1.08	29.7	0.78
Nurses, Licensed	70.8	163.8	0.43	176.3	0.40	129.7	0.55	78.0	0.91
Ancillary Nursing Personnel	6.0	30.0	0.20	24.8	0.24	16.8	0.36	9.9	0.61
All Other Personnel	170.7	318.6	0.54	406.7	0.42	301.4	0.57	206.0	0.83
Total FTEs	270.6	524.6	0.52	619.1	0.44	469.3	0.58	323.6	0.84
Total Hospital:	Contract with:			care-certified S				Nursery:	_
Beds Set Up & Staffed 28	Health Maintenance	. Yes	Α	verage Beds Us	ed	1	Bassi	nets	0

Yes

Yes

Organization (HMO)

Organization (PPO)

Preferred Provider

Discharges

Inpatient Days

# **132 Stoughton Hospital Association** Stoughton, WI 53589

-		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	09/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	16	605	1,880	32.2%	5.2	3.1
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	5	0	0	0	0.0%	0.0	0.0
Psychiatric	1	8	115	1,643	56.3%	4.5	14.3
Alcoholism/chemical dependency	2	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	1	4	17	109	7.5%	0.3	6.4
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	22	0	22.0	Surgical Personnel	1	2	1.8
Physicians & Dentists	2	0	2.0	Radiological Services Personnel	3	18	13.0
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	0	3	1.9
Dental Hygienists	0	0	0.0	Occupational Therapists	0	4	2.7
Registered Nurses	27	54	61.1	Occupational Therapy Assistants/Aides	0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists	4	10	9.5
Licensed Practical Nurses	1	1	1.0	Physical Therapy Assistants/Aides	1	2	1.6
Ancillary Nursing Personnel	2	5	5.7	Recreational Therapists	1	0	1.0
Physician Assistants	2	1	2.0	Dietitians & Nutritionists	0	2	0.9
Nurse Practitioners	0	0	0.0	Psychologists	0	0	0.0
Certified Registered Nurse Anesthetists	3	3	4.3	Social Workers	1	2	2.5
Clinical Nurse Specialists	0	1	8.0	All Other Health Professionals	16	22	28.5
Health Info Mgmt-Administrators/Technicians	5	5	7.7	All Other Personnel	46	61	72.9
Pharmacy Personnel	4	3	5.0				
Clinical Laboratory Personnel	1	9	6.1	1	Total 142	211	257.0

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

## 132 Stoughton Hospital Association

Stoughton, WI 53589			All GMS Hos	spitals	Analysis Are	a	Volume Gr	oup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	1 Value	Ratio	3 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	<b>Gross Patient Revenue</b>									
Medicare	\$85,373,091	49.7%	48.2%	1.03	43.0%	1.16	50.4%	0.99	48.4%	1.03
Medical Assistance	\$16,465,265	9.6%	14.2%	0.67	12.2%	0.79	11.9%	0.80	10.0%	0.96
Commercial	\$66,573,253	38.7%	32.4%	1.20	35.7%	1.09	34.9%	1.11	39.6%	0.98
All Other	\$3,500,372	2.0%	5.2%	0.39	9.2%	0.22	2.7%	0.74	2.0%	1.00
Deductions as % of Total Gro										
Medicare	\$60,584,375	35.2%	37.1%	0.95	33.3%	1.06	34.8%	1.01	34.0%	1.04
Medical Assistance	\$13,191,423	7.7%	11.2%	0.69	9.7%	0.79	8.4%	0.91	8.5%	0.90
Commercial	\$28,776,571	16.7%	14.9%	1.12	17.9%	0.94	13.4%	1.25	17.2%	0.97
Charity Care	\$617,273	0.4%	0.7%	0.49	0.6%	0.58	0.7%	0.52	0.4%	0.97
Bad Debt	\$1,885,000	1.1%	0.8%	1.29	0.9%	1.20	1.0%	1.14	1.0%	1.09
All Other	\$1,936,266	1.1%	3.1%	0.36	5.1%	0.22	1.9%	0.61	1.0%	1.11
Total Deductions	\$106,990,908	62.2%	67.9%	0.92	67.5%	0.92	60.1%	1.04	62.2%	1.00
Other Revenue & Net Gains of	l	92.2.70	9.19.70		91 . 9./			!:٧:		! ! ! • • • .
Other Revenue as % of Total		3.6%	6.4%	0.57	3.6%	1.00	3.7%	0.99	4.2%	0.86
Net Gains/Losses as % of N		25.0%	11.1%	2.26	53.3%	0.47	21.8%	1.15	N/A	N/A
Expenses as % of Total Expe							<del>T</del>			
Salary/Fringe Benefits	\$26,959,663	46.8%	41.6%	1.13	45.0%	1.04	46.1%	1.01	47.1%	0.99
Supplies & Services	\$26,534,716	46.1%	52.7%	0.87	48.7%	0.95	46.6%	0.99	44.5%	1.03
Capital Component	\$4,125,376	7.2%	5.7%	1.25	6.4%	1.12	7.3%	0.99	8.3%	0.86
Fiscal Statistics	μ					!::! <del>*</del>	<i>! .</i>			
Operating Margin (%)		14.5%	6.4%	2.27	3.7%	3.87	8.5%	1.69	14.0%	1.04
Total Hospital Net Income (	26)	18.4%	7.1%	2.59	7.7%	2.40	10.7%	1.72	12.2%	1.51
Return on Equity (%)	70)	12.9%	3.1%	4.20	3.8%	3.37	2.9%	4.46	8.0%	1.60
Current Ratio		9.6	2.9	3.33	3.0	3.15	1.7	5.56	6.3	1.51
Days in Net Patient Account	ts Receivable	42.8	85.9	0.50	65.9	0.65	136.5	0.31	44.6	0.96
Average Payment Period	is receivable	39.0	125.5	0.31	98.2	0.40	286.0	0.14	48.4	0.81
Equity Financing (%)		85.3%	57.8%	1.48	50.5%	1.69	49.5%	1.72	82.5%	1.03
Long-Term Debt to Equity R	atio	0.1	0.4	0.22	0.4	0.21	0.6	0.14	0.1	0.74
Times Interest Earned	adio	40.1	12.0	3.33	9.1	4.41	15.7	2.56	19.4	2.07
Total Asset Turnover		0.7	0.4	1.56	0.5	1.40	0.3	2.53	0.7	0.99
Average Age of Plant (Years	a)	13.5	19.6	0.69	15.8	0.86	26.1	0.52	12.5	1.09
Increase (Decrease) Total N		14.4%	3.9%	3.64	7.9%	1.81	9.7%	1.48	21.3%	0.67
Outpatient Gross Revenue		88.9%	67.6%	1.31	64.7%	1.37	84.3%	1.46	86.4%	1.03
Net Revenue Statistics	(70 OF TOTAL OF TV)	00.970	07.070	ا ا دِد ا	04.7.70	!!	04.57	1.05	00.470	1.05
Inpatient Net Revenue per I	Discharge	\$11,792	\$19,469	0.61	\$21,761	0.54	\$14,823	0.80	\$17,182	0.69
Inpatient Net Revenue per I	· ·	\$2,019	\$3,859	0.52	\$4,214	0.48	\$3,524	0.57	\$2,634	0.09
Outpatient Net Revenue per		\$703	\$875	0.80	\$819	0.46	\$832	0.37	\$619	1.14
		:	· · · · · · · · · · · · · · · · · · ·		φοισ	0.00			*	1.14
Income Stat		01-0-0-		sets	<b>#40.000.000</b>			ties & Fun	d Balances	004 547
Gross Patient Revenue (GPR)	\$171,911,981		sh Equivalents		\$46,033,889		ent Liabilities			5,831,547
Less Deductions	\$106,990,908		Receivables		\$7,605,291		-Term Debt			,501,066
Net Patient Revenue	\$64,921,073	Other Rece	eivables		\$125,487		Liabilities			,557,211
Plus Other Revenue	\$2,450,080				407 505 000	Sub	ototal		\$14	,889,824
Total Revenue	\$67,371,153		lings & Equipmen	ıt (Net)	\$27,505,908	:			*	004 700
Less Expenses	\$57,619,755	Other Asse	īS		\$19,824,032		stricted Fund Ba			,204,783
Non-Operating Gains/Losses	\$3,248,303				<b>* * * * * * * * * *</b>		icted Fund Balaı			2,843,332
Net Income	\$12,999,701	Total Asset	S		\$101,094,607	Total	Liabilities & Fun	d Balance	\$101	,094,607

## **133 Door County Medical Center**

323 South 18th Avenue Sturgeon Bay, WI 54235 920-743-5566 Fiscal Year: 07/01 to 06/30

Type: GMS

Control:

Critical Access Hospital Religious Organization County: Door

Analysis Area: Northeastern (4)

Volume Group: 5

Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:	<u> </u>	Newborn	Nursery:	
Total FTEs	483.5	524.6	0.92	428.2	1.13	359.2	1.35	477.4	1.01
All Other Personnel	312.8	318.6	0.98	250.7	1.25	205.0	1.53	316.7	0.99
Ancillary Nursing Personnel	21.1	30.0	0.70	23.0	0.92	25.6	0.82	4.8	4.39
Nurses, Licensed	117.0	163.8	0.71	144.4	0.81	117.7	0.99	106.4	1.10
Administrators	32.6	12.3	2.65	10.2	3.21	10.9	2.99	49.5	0.66
FTEs per 100 Patient Census (Adjust	ted)			[					
Total FTEs	596.8	746.0	0.80	819.1	0.73	418.9	1.42	535.7	1.11
All Other Personnel	386.1	453.0	0.85	479.5	0.81	239.1	1.61	355.4	1.09
Ancillary Nursing Personnel	26.0	42.6	0.61	44.0	0.59	29.9	0.87	5.4	4.82
Nurses, Licensed	144.5	232.9	0.62	276.2	0.52	137.2	1.05	119.4	1.21
Administrators	40.2	17.5	2.30	19.4	2.07	12.7	3.16	55.6	0.72
Full-Time Equivalents (FTEs)									
Non-Emergency Visits Emergency Visits	180,840 13,826	131,799 16,822	1.37 0.82	197,548 18,660	0.92 0.74	92,528 17,976	1.95 0.77	200,576 15,892	0.90 0.87
Outpatient Visits	4.3%	19.0/0	0.43			10.070	U.J <del>1</del>		
Inpatient as % of All Surgeries	4.5%	4,208 19.0%	0.80	12.1%	0.37	13.0%	0.34	5,246 6.7%	0.67
Inpatient Outpatient	3,362	4,208	0.16	6,019	0.56	2,735	1.23	232 3,248	1.04
Surgical Operations	157	989	0.16	829	0.19	409	0.38	232	0.68
Total Hospital	3.5	4.9	0.73	<del>4</del> .3	0.03	<b>4.4</b>	0.81	2.8	1.25
Pediatrics	0.0	3.8	N/A	2.9 4.3	N/A 0.83	0.0 4.4	N/A	0.0	N/A
Obstetrics	2.3	2.4	0.96	2.4 2.9	0.97	2.3	1.01	2.3	1.00
Adult Medical-Surgical	4.7	4.5	1.03	4.0	1.15	4.2	1.12	4.8	0.98
Average Length of Stay (Days)	4 7	4.5	4.00	10	445	4.0	440	4.6	0.00
Total Hospital	10.7	44.9	0.24	<del>44</del> .4	0.24	29.6	0.30	13.1	0.81
Pediatrics	0.0	1.7	N/A	0.4 44.4	N/A 0.24	0.0	N/A 0.36	0.0	N/A
Obstetrics	0.9	5.0	0.18	4.3	0.21		0.30	1.1	0.80
Adult Medical-Surgical	7.1	24.9	0.29	24.8	0.29	15.8 2.9	0.45	9.9	0.72
Average Census (Patients)	7.4	04.0	0.00	04.0	0.00	45.0	0.45	0.0	0.70
Total Hospital	42.7%	61.6%	0.69	53.2%	0.80	59.6%	0.72	52.6%	0.81
Pediatrics	0.0%	67.0%	N/A	19.4%	N/A	0.0%	N/A	0.0%	N/A
Obstetrics	17.9%	41.1%	0.43	36.7%	0.02	34.5%	0.52	22.4%	0.80
Adult Medical-Surgical	44.5%	61.5%	0.72	54.9%	0.81	54.8%	0.81	61.8%	0.72
Occupancy Rate (%)	1 1 2020	value	rano	Value	rtatio	Value	rane	1 1 2022	rtatio
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
			•	4		5	•		
		All GMS Ho	ospitals	Analysis	Area	Volume G	roup	FY 2023 vs.	. 2022

Total Hospital:	
Beds Set Up & Staffed	25
Discharges	1,099
Inpatient Days	3,900

ntract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

Yes Medicare-certified Swin
Average Beds Used
Discharges
Inpatient Days
Yes

Newborn Nursery:5Bassinets650Total Births126586Newborn Days258

# **133 Door County Medical Center** Sturgeon Bay, WI 54235

<b>5</b>		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	16	557	2,601	44.5%	7.1	4.7
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	5	140	326	17.9%	0.9	2.3
Psychiatric	4	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	4	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	4	317	973	66.6%	2.7	3.1
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	39	3	40.2	Surgical Personnel		3	5	6.8
Physicians & Dentists	28	5	29.8	Radiological Services Personnel		9	14	22.1
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		4	9	9.4
Dental Hygienists	0	4	2.3	Occupational Therapists		3	5	5.8
Registered Nurses	56	96	109.6	Occupational Therapy Assistants/Aides		1	1	1.5
Certified Nurse Midwives	0	0	0.0	Physical Therapists		11	11	17.8
Licensed Practical Nurses	16	20	27.2	Physical Therapy Assistants/Aides		2	6	5.5
Ancillary Nursing Personnel	16	35	26.0	Recreational Therapists		0	1	8.0
Physician Assistants	2	2	2.8	Dietitians & Nutritionists		0	4	2.8
Nurse Practitioners	6	2	7.6	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		9	1	9.5
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		54	27	70.2
Health Info Mgmt-Administrators/Technicians	9	4	11.5	All Other Personnel		102	78	142.4
Pharmacy Personnel	9	5	10.6					
Clinical Laboratory Personnel	19	5	20.4		Total	406	357	596.8

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 133 Door County Medical Center

Sturgeon Bay, WI 54235	•		All GMS Ho	spitals	Analysis Are	a	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	4 Value	Ratio	5 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$132,316,535	58.9%	48.2%	1.22	48.2%	1.22	51.3%	1.15	57.7%	1.02
Medical Assistance	\$21,107,625	9.4%	14.2%	0.66	12.5%	0.75	15.3%	0.61	9.3%	1.01
Commercial	\$62,025,291	27.6%	32.4%	0.85	33.9%	0.82	29.5%	0.94	28.8%	0.96
All Other	\$9,244,989	4.1%	5.2%	0.79	5.4%	0.76	3.8%	1.08	4.2%	0.97
Deductions as % of Total Gros										
Medicare	\$79,992,659	35.6%	37.1%	0.96	37.4%	0.95	39.7%	0.90	34.0%	1.05
Medical Assistance	\$14,770,002	6.6%	11.2%	0.59	10.1%	0.65	12.1%	0.54	5.3%	1.24
Commercial	\$18,948,835	8.4%	14.9%	0.57	15.8%	0.53	13.1%	0.64	8.7%	0.97
Charity Care	\$2,101,235	0.9%	0.7%	1.28	0.5%	1.76	0.8%	1.14	1.0%	0.90
Bad Debt	\$1,294,647	0.6%	0.8%	0.68	0.8%	0.74	1.2%	0.49	0.7%	0.82
All Other	\$4,611,529	2.1%	3.1%	0.66	3.5%	0.58	2.2%	0.92	2.4%	0.85
Total Deductions	\$121,718,907	54.2%	67.9%	0.80	68.2%	0.79	69.2%	0.78	52.2%	1.04
Other Revenue & Net Gains o										
Other Revenue as % of Tota		3.2%	6.4%	0.49	3.6%	0.87	3.8%	0.82	4.9%	0.65
Net Gains/Losses as % of N		86.5%	11.1%	7.82	14.6%	5.93	15.2%	5.68	N/A	N/A
Expenses as % of Total Exper										
Salary/Fringe Benefits	\$64,001,399	60.7%	41.6%	1.46	43.1%	1.41	40.1%	1.51	61.2%	0.99
Supplies & Services	\$36,781,285	34.9%	52.7%	0.66	50.8%	0.69	54.4%	0.64	33.8%	1.03
Capital Component	\$4,680,655	4.4%	5.7%	0.77	6.2%	0.72	5.5%	0.81	5.0%	0.89
Fiscal Statistics										
Operating Margin (%)		0.8%	6.4%	0.13	10.1%	0.08	5.0%	0.16	13.1%	0.06
Total Hospital Net Income (%	<b>(a)</b>	5.8%	7.1%	0.81	11.6%	0.50	5.8%	0.99	6.9%	0.84
Return on Equity (%)	<b>0</b> )	4.6%	3.1%	1.49	7.9%	0.58	2.3%	1.97	5.5%	0.83
Current Ratio		2.8	2.9	0.96	6.2	0.45	2.8	0.98	3.7	0.74
Days in Net Patient Accounts	s Receivable	45.8	85.9	0.53	54.4	0.84	86.5	0.53	45.7	1.00
Average Payment Period	o i todolivablo	41.5	125.5	0.33	44.2	0.94	128.9	0.32	43.8	0.95
Equity Financing (%)		87.1%	57.8%	1.51	79.9%	1.09	62.5%	1.39	85.4%	1.02
Long-Term Debt to Equity Ra	atio	0.0	0.4	0.11	0.1	0.29	0.3	0.14	0.1	0.78
Times Interest Earned	atio	73.9	12.0	6.14	18.0	4.12	12.9	5.72	25.7	2.88
Total Asset Turnover		0.8	0.4	1.76	0.7	1.12	0.4	1.90	0.8	0.88
Average Age of Plant (Years	<b>\</b>	18.3	19.6	0.94	11.5	1.60	21.5	0.85	16.7	1.10
Increase (Decrease) Total N		-5.9%	3.9%	N/A	3.8%	N/A	0.2%	0.65 N/A	18.6%	N/A
Outpatient Gross Revenue (		88.6%		1.31	75.5%	1.17	74.2%	1.19	85.5%	1.04
Net Revenue Statistics	70 OF TOTAL OF TY	00.070	67.6%	ا ا دور ا	13.370	!:!!	1.4.4.70		00.070	1.04
Inpatient Net Revenue per D	Nicebargo	\$10,572	\$19,469	0.54	\$14,714	0.72	\$12,524	0.84	\$9,604	1.10
Inpatient Net Revenue per D		\$2,120	\$3,859	0.55	\$3,218	0.72	\$2,770	0.84	\$2,575	0.82
Outpatient Net Revenue per		\$473	\$875	0.54	\$732	0.65	\$2,770 \$766	0.62		1.08
		φ473		-	φ13Z	0.03			\$436	1.00
Income State				sets	40.070.704	: _		ties & Fun	d Balances	. =0.4.0=0
Gross Patient Revenue (GPR)	\$224,694,440		sh Equivalents		\$9,876,724		nt Liabilities			1,594,950
Less Deductions	\$121,718,907		Receivables		\$12,917,298	. •	Term Debt			5,203,604
Net Patient Revenue	\$102,975,533	Other Rece	eivables		\$843,468		Liabilities			1,534,862
Plus Other Revenue	\$3,357,935				045.070.005	Sub	ototal		\$18	8,333,416
Total Revenue	\$106,333,468		lings & Equipmer	nt (Net)	\$45,273,337		<del> </del>		<b>.</b>	
Less Expenses	\$105,463,339	Other Asse	ets		\$72,758,840		stricted Fund Ba			3,336,251
Non-Operating Gains/Losses	\$5,597,633				* :		icted Fund Bala			1,529,314
Net Income	\$6,467,762	Total Asset	S		\$141,669,667	Iotal	Liabilities & Fun	d Balance	\$141	1,669,667

#### 314 Aurora Medical Center - Summit

36500 Aurora Drive Summit, WI 53066 262-560-6151 Fiscal Year:

Control:

Type: GMS

General Medical & Surgical

Other Not-For-Profit

01/01 to 12/31

County: Analysis Area: Waukesha Southeastern (2A)

Volume Group: 6

		All GMS Hospitals		Analysis Area 2A		Volume Group 6		FY 2023 vs.	. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	54.9%	61.5%	0.89	63.8%	0.86	62.5%	0.88	73.6%	0.75
Obstetrics	30.7%	41.1%	0.75	44.7%	0.08	35.5%	0.87	31.6%	0.97
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	90.3%	N/A	0.0%	N/A
Total Hospital	50.8%	61.6%	0.82	63.4%	0.80	61.3%	0.83	62.7%	0.81
Average Census (Patients)									
Adult Medical-Surgical	41.8	24.9	1.68	22.9	1.82	27.9	1.50	42.7	0.98
Obstetrics	3.7	5.0	0.74	5.1	0.73	4.2	0.88	3.8	0.97
Pediatrics	0.0	1.7	N/A	0.0	N/A	3.6	N/A	0.0	N/A
Total Hospital	59.4	44.9	1.32	42.7	1.39	54.3	1.09	62.0	0.96
Average Length of Stay (Days)									
Adult Medical-Surgical	4.0	4.5	0.87	4.3	0.91	4.4	0.89	4.7	0.85
Obstetrics	2.2	2.4	0.91	2.3	0.95	2.4	0.92	2.1	1.05
Pediatrics	0.0	3.8	N/A	0.0	N/A	3.4	N/A	0.0	N/A
Total Hospital	4.4	4.9	0.90	4.5	0.98	4.7	0.93	4.7	0.93
Surgical Operations									
Inpatient	1,393	989	1.41	1,038	1.34	1,120	1.24	1,306	1.07
Outpatient	5,138	4,208	1.22	4,019	1.28	5,321	0.97	4,844	1.06
Inpatient as % of All Surgeries	21.3%	19.0%	1.12	20.5%	1.04	17.4%	1.23	21.2%	1.00
Outpatient Visits									
Non-Emergency Visits	111,001	131,799	0.84	117,094	0.95	201,183	0.55	104,778	1.06
Emergency Visits	19,220	16,822	1.14	18,746	1.03	23,507	0.82	18,299	1.05
Full-Time Equivalents (FTEs)									
Administrators	12.0	17.5	0.69	14.2	0.85	18.1	0.66	13.0	0.92
Nurses, Licensed	358.1	232.9	1.54	188.0	1.91	312.2	1.15	316.8	1.13
Ancillary Nursing Personnel	83.5	42.6	1.96	37.4	2.23	44.9	1.86	75.1	1.11
All Other Personnel	722.9	453.0	1.60	333.2	2.17	592.5	1.22	712.2	1.02
Total FTEs	1,176.6	746.0	1.58	572.8	2.05	967.7	1.22	1,117.0	1.05
FTEs per 100 Patient Census (Adjusted)									
Administrators	7.4	12.3	0.60	10.1	0.73	9.7	0.76	7.0	1.06
Nurses, Licensed	220.8	163.8	1.35	134.3	1.64	167.7	1.32	169.7	1.30
Ancillary Nursing Personnel	51.5	30.0	1.72	26.7	1.93	24.1	2.14	40.2	1.28
					4 0 -		4 40		

1.40

1.38

238.0

409.2

Total Hospital:	
Beds Set Up & Staffed	117
Discharges	4,951
Inpatient Days	21,683

All Other Personnel

Total FTEs

725.3

Contract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

445.7

Yes Yes

318.6

524.6

Medicare-certified Swing Beds:New Average Beds Used0Discharges0Inpatient Days0

1.87

1.77

318.3

519.9

Newborn Nursery:
Bassinets 14
Total Births 503
Newborn Days 884

1.40

1.40

381.5

598.3

1.17

1.21

## 314 Aurora Medical Center - Summit

Summit, WI 53066

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	76	3,846	15,242	54.9%	41.8	4.0
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	1	8	125	1,355	46.4%	3.7	10.8
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	1	0	39	90	0.0%	0.2	2.3
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	12	611	1,346	30.7%	3.7	2.2
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	14	322	3,019	59.1%	8.3	9.4
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	1	7	61	631	24.7%	1.7	10.3
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	12	0	12.0	Surgical Personnel	28	8	31.2
Physicians & Dentists	87	30	101.6	Radiological Services Personnel	42	29	58.0
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	8	12	12.8
Dental Hygienists	0	0	0.0	Occupational Therapists	4	15	9.2
Registered Nurses	249	142	316.8	Occupational Therapy Assistants/Aides	0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists	18	18	25.0
Licensed Practical Nurses	16	7	19.0	Physical Therapy Assistants/Aides	3	3	3.3
Ancillary Nursing Personnel	40	97	83.5	Recreational Therapists	0	0	0.0
Physician Assistants	19	7	22.1	Dietitians & Nutritionists	4	0	4.0
Nurse Practitioners	15	9	19.4	Psychologists	2	0	2.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers	6	4	6.0
Clinical Nurse Specialists	3	0	3.0	All Other Health Professionals	74	31	86.4
Health Info Mgmt-Administrators/Technicians	31	10	38.5	All Other Personnel	174	81	205.8
Pharmacy Personnel	20	11	20.7				
Clinical Laboratory Personnel	26	14	35.0	1	Total 929	552	1,176.6

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

### 314 Aurora Medical Center - Summit

Summit, WI 53066			All GMS Ho	spitals	Analysis Are	a	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	2A Value	Ratio	6 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$336,437,903	51.0%	48.2%	1.06	53.0%	0.96	44.9%	1.14	50.4%	1.01
Medical Assistance	\$53,025,209	8.0%	14.2%	0.57	11.4%	0.71	18.0%	0.45	8.0%	1.01
Commercial	\$243,857,757	37.0%	32.4%	1.14	32.8%	1.13	32.5%	1.14	37.5%	0.99
All Other	\$26,450,779	4.0%	5.2%	0.77	2.8%	1.44	4.6%	0.88	4.1%	0.98
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$270,957,142	41.1%	37.1%	1.11	43.5%	0.94	35.8%	1.15	40.2%	1.02
Medical Assistance	\$44,035,466	6.7%	11.2%	0.60	9.4%	0.71	14.0%	0.48	6.6%	1.02
Commercial	\$110,457,837	16.7%	14.9%	1.12	15.9%	1.06	13.9%	1.21	16.4%	1.02
Charity Care	\$3,888,547	0.6%	0.7%	0.81	0.8%	0.72	0.5%	1.11	0.7%	0.79
Bad Debt	\$4,660,822	0.7%	0.8%	0.83	0.9%	0.79	0.8%	0.85	0.8%	0.91
All Other	\$14,396,897	2.2%	3.1%	0.70	1.8%	1.24	2.9%	0.76	2.3%	0.96
Total Deductions	\$448,396,711	68.0%	67.9%	1.00	72.2%	0.94	67.9%	1.00	67.0%	1.01
Other Revenue & Net Gains o										
Other Revenue as % of Tota		1.3%	6.4%	0.20	4.3%	0.30	6.1%	0.21	0.5%	2.33
Net Gains/Losses as % of N	let Income	0.1%	11.1%	0.01	N/A	N/A	10.0%	0.01	N/A	N/A
Expenses as % of Total Expenses	nses									
Salary/Fringe Benefits	\$65,921,800	38.7%	41.6%	0.93	38.8%	1.00	43.9%	0.88	37.7%	1.03
Supplies & Services	\$84,420,136	49.5%	52.7%	0.94	53.3%	0.93	49.1%	1.01	50.4%	0.98
Capital Component	\$20,158,991	11.8%	5.7%	2.06	7.9%	1.49	6.9%	1.71	12.0%	0.99
Fiscal Statistics										
Operating Margin (%)		20.4%	6.4%	3.20	9.2%	2.22	7.1%	2.87	17.5%	1.16
Total Hospital Net Income (9	%)	20.4%	7.1%	2.87	8.1%	2.51	7.8%	2.60	17.5%	1.16
Return on Equity (%)	,	7.7%	3.1%	2.50	4.9%	1.56	2.1%	3.65	6.2%	1.24
Current Ratio		36.2	2.9	12.61	12.4	2.93	2.2	16.41	32.3	1.12
Days in Net Patient Account	s Receivable	47.3	85.9	0.55	50.4	0.94	119.9	0.39	50.2	0.94
Average Payment Period		25.8	125.5	0.21	31.3	0.82	229.7	0.11	29.0	0.89
Equity Financing (%)		97.9%	57.8%	1.70	85.9%	1.14	53.3%	1.84	95.0%	1.03
Long-Term Debt to Equity R	atio	0.0	0.4	0.00	0.1	0.02	0.5	0.00	0.0	0.76
Times Interest Earned		8.2	12.0	0.68	8.8	0.93	9.1	0.90	6.6	1.25
Total Asset Turnover		0.4	0.4	0.88	0.6	0.62	0.3	1.41	0.4	1.07
Average Age of Plant (Years	s)	7.0	19.6	0.36	11.9	0.59	25.3	0.28	7.0	1.00
Increase (Decrease) Total N		5.6%	3.9%	1.42	0.8%	6.69	4.1%	1.36	1.3%	4.27
Outpatient Gross Revenue (		65.9%	67.6%	0.97	68.7%	0.96	71.5%	0.92	65.3%	1.01
Net Revenue Statistics										
Inpatient Net Revenue per D	Discharge	\$16,186	\$19,469	0.83	\$14,690	1.10	\$18,306	0.88	\$16,224	1.00
Inpatient Net Revenue per D		\$3,967	\$3,859	1.03	\$3,206	1.24	\$3,976	1.00	\$3,287	1.21
Outpatient Net Revenue per	-	\$1.044	\$875	1.19	\$746	1.40	\$752	1.39	\$1.034	1.01
Income State	ement		Δς	sets	* -	:	l iahili	ties & Fund	d Balances	
Gross Patient Revenue (GPR)	\$659,771,648	Cash & Ca	sh Equivalents	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	\$368,745,373	Curre	nt Liabilities	tioo a r an		1,113,975
Less Deductions	\$448,396,711		Receivables		\$27,404,190		Term Debt			\$490,490
Net Patient Revenue	\$211,374,937	Other Rece			\$81,372		Liabilities			\$130,156
Plus Other Revenue	\$2,719,260	2000	35.00		ΨΟ1,012		ototal			,734,621
Total Revenue	\$214,094,198	Land Build	lings & Equipmer	nt (Net)	\$166,861,309	: Cab			ΨΠ	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
Less Expenses	\$170,500,927	Other Asse		(. 101)	\$6,411,314	Unres	stricted Fund Ba	lance	\$557	7,768,939
Non-Operating Gains/Losses	\$37,610	5 0 101 7 1030			ψυ, τιι, υ Ι τ		icted Fund Bala		ΨΟΟΙ	\$0
Net Income	\$43,630,881	Total Asset	9		\$569,503,558		Liabilities & Fun		\$560	9,503,560
NOTHOUTIC	Ψ43,030,001	, Iolai Assel	J		ψυυυ,υυυ,υυυ	iolai	LIGDIIIIGS & FUI	u Dalalice	ψυθε	,,505,500

## 134 St Mary's Hospital of Superior

3500 Tower Avenue Superior, WI 54880 715-392-8281 Fiscal Year: Type:

Control:

GMS

GMS
Critical Access Hospital

Other Not-For-Profit

07/01 to 06/30

County: Analysis Area: Douglas Western Lake Superior (7)

Volume Group: 5

		All GMS Ho	spitals	Analysis 7	Area	Volume G 5	roup	FY 2023 vs	. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	20.4%	61.5%	0.33	31.6%	0.65	54.8%	0.37	16.8%	1.22
Obstetrics	0.0%	41.1%	N/A	23.2%	N/A	34.5%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	20.4%	61.6%	0.33	33.6%	0.61	59.6%	0.34	16.8%	1.22
Average Census (Patients)									
Adult Medical-Surgical	5.1	24.9	0.21	6.2	0.82	15.8	0.32	4.2	1.22
Obstetrics	0.0	5.0	N/A	1.0	N/A	2.9	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	5.1	44.9	0.11	7.7	0.66	29.6	0.17	4.2	1.22
Average Length of Stay (Days)									
Adult Medical-Surgical	5.0	4.5	1.10	4.5	1.12	4.2	1.20	4.8	1.03
Obstetrics	0.0	2.4	N/A	2.2	N/A	2.3	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	5.0	4.9	1.04	4.7	1.06	4.4	1.15	4.9	1.02
Surgical Operations									
Inpatient	6	989	0.01	53	0.11	409	0.01	4	1.50
Outpatient	2,572	4,208	0.61	1,137	2.26	2,735	0.94	2,487	1.03
Inpatient as % of All Surgeries	0.2%	19.0%	0.01	4.4%	0.05	13.0%	0.02	0.2%	1.45
Outpatient Visits									
Non-Emergency Visits	53,719	131,799	0.41	38,279	1.40	92,528	0.58	50,384	1.07
Emergency Visits	14,206	16,822	0.84	7,241	1.96	17,976	0.79	14,152	1.00
Full-Time Equivalents (FTEs)									
Administrators	1.0	17.5	0.06	2.3	0.43	12.7	0.08	1.0	1.00
Nurses, Licensed	202.0	232.9	0.87	73.5	2.75	137.2	1.47	129.2	1.56
Ancillary Nursing Personnel	25.0	42.6	0.59	11.3	2.20	29.9	0.83	10.5	2.39
All Other Personnel	233.2	453.0	0.51	164.2	1.42	239.1	0.98	218.0	1.07
Total FTEs	461.2	746.0	0.62	251.4	1.83	418.9	1.10	358.6	1.29
FTEs per 100 Patient Census (Adjusted)									
Administrators	0.8	12.3	0.06	3.5	0.22	10.9	0.07	1.0	0.76
Nurses, Licensed	158.2	163.8	0.97	111.2	1.42	117.7	1.34	132.7	1.19
Ancillary Nursing Personnel	19.5	30.0	0.65	17.1	1.14	25.6	0.76	10.7	1.82
All Other Personnel	182.6	318.6	0.57	248.5	0.74	205.0	0.89	224.0	0.82
Total FTEs	361.1	524.6	0.69	380.3	0.95	359.2	1.01	368.5	0.98
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	Nursery:	

iotai Hospitai:	
Beds Set Up & Staffed	25
Discharges	371
Inpatient Days	1,866

Contract with:

Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

Yes Yes Medicare-certified Swing Beds: Average Beds Used Discharges Inpatient Days Newborn Nursery:

8 Bassinets
70 Total Births
1,283 Newborn Days

0

0

0

# **134 St Mary's Hospital of Superior** Superior, WI 54880

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care ´	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	25	374	1,866	20.4%	5.1	5.0
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	3	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	3	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency		0		0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	3	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0
Burn Care	3	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	1	0	1.0	Surgical Personnel	1	4	4.2
Physicians & Dentists	11	21	23.6	Radiological Services Personnel	7	12	19.4
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	0	3	5.7
Dental Hygienists	0	0	0.0	Occupational Therapists	1	5	4.1
Registered Nurses	14	90	139.5	Occupational Therapy Assistants/Aides	0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists	3	9	9.6
Licensed Practical Nurses	21	36	47.7	Physical Therapy Assistants/Aides	0	0	0.0
Ancillary Nursing Personnel	2	16	25.0	Recreational Therapists	0	0	0.0
Physician Assistants	9	2	10.2	Dietitians & Nutritionists	0	0	0.0
Nurse Practitioners	9	8	14.9	Psychologists	0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers	0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals	18	15	28.5
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel	32	34	54.8
Pharmacy Personnel	45	10	48.6				
Clinical Laboratory Personnel	9	12	20.5	Τ	otal 184	279	461.2

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

# 134 St Mary's Hospital of Superior

Superior, WI 54880	1101		All GMS Ho	ospitals	Analysis A	∖rea	Volume (	Group	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	7 Value	Ratio	5 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	<b>Gross Patient Revenue</b>									
Medicare	\$98,185,791	46.5%	48.2%	0.97	52.4%	0.89	51.3%	0.91	44.8%	1.04
Medical Assistance	\$34,873,598	16.5%	14.2%	1.16	16.1%	1.03	15.3%	1.08	17.4%	0.95
Commercial	\$74,417,887	35.2%	32.4%	1.09	25.8%	1.36	29.5%	1.19	35.5%	0.99
All Other	\$3,652,042	1.7%	5.2%	0.33	5.6%	0.31	3.8%	0.45	2.3%	0.75
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$60,155,447	28.5%	37.1%	0.77	28.7%	0.99	39.7%	0.72	27.2%	1.05
Medical Assistance	\$25,223,255	11.9%	11.2%	1.07	11.1%	1.08	12.1%	0.99	12.5%	0.95
Commercial	\$21,728,979	10.3%	14.9%	0.69	5.9%	1.74	13.1%	0.78	9.4%	1.09
Charity Care	\$1,395,494	0.7%	0.7%	0.91	0.4%	1.64	0.8%	0.81	0.8%	0.78
Bad Debt	\$4,256,901	2.0%	0.8%	2.38	1.5%	1.35	1.2%	1.70	2.5%	0.81
All Other	\$161,942	0.1%	3.1%	0.02	2.7%	0.03	2.2%	0.03	0.4%	0.20
Total Deductions	\$112,922,018	53.5%	67.9%	0.79	50.3%	1.06	69.2%	0.77	52.9%	1.01
Other Revenue & Net Gains of										
Other Revenue as % of Tota		2.7%	6.4%	0.43	1.5%	1.80	3.8%	0.72	3.9%	0.70
Net Gains/Losses as % of N	let Income	12.2%	11.1%	1.10	27.6%	0.44	15.2%	0.80	N/A	N/A
Expenses as % of Total Expe	nses									
Salary/Fringe Benefits	\$44,741,897	55.9%	41.6%	1.35	49.7%	1.13	40.1%	1.40	57.6%	0.97
Supplies & Services	\$32,132,532	40.2%	52.7%	0.76	43.4%	0.93	54.4%	0.74	38.6%	1.04
Capital Component	\$3,114,866	3.9%	5.7%	0.68	6.9%	0.56	5.5%	0.71	3.8%	1.04
Fiscal Statistics										
Operating Margin (%)		20.8%	6.4%	3.26	9.6%	2.17	5.0%	4.18	19.1%	1.09
Total Hospital Net Income (	%)	23.0%	7.1%	3.24	12.8%	1.80	5.8%	3.95	16.0%	1.43
Return on Equity (%)		12.9%	3.1%	4.23	1.6%	8.12	2.3%	5.59	8.8%	1.47
Current Ratio		38.7	2.9	13.48	1.3	28.81	2.8	13.83	15.4	2.52
Days in Net Patient Account	ts Receivable	34.1	85.9	0.40	276.9	0.12	86.5	0.39	34.3	0.99
Average Payment Period		15.8	125.5	0.13	717.7	0.02	128.9	0.12	36.1	0.44
Equity Financing (%)		97.7%	57.8%	1.69	40.6%	2.41	62.5%	1.56	94.9%	1.03
Long-Term Debt to Equity R	atio	0.0	0.4	N/A	0.9	N/A	0.3	N/A	0.0	N/A
Times Interest Earned		98,332.1	12.0	8,171.8	29.2	3,366.4	12.9	7,604.6	6,491.9	15.15
Total Asset Turnover		0.5	0.4	1.28	0.1	4.53	0.4	1.39	0.6	0.96
Average Age of Plant (Years	s)	11.7	19.6	0.60	54.5	0.21	21.5	0.54	12.0	0.98
Increase (Decrease) Total N	let Patient Revenue	9.1%	3.9%	2.31	7.7%	1.18	0.2%	47.72	11.2%	0.82
Outpatient Gross Revenue	(% of Total GPR)	95.2%	67.6%	1.41	88.6%	1.07	74.2%	1.28	95.1%	1.00
Net Revenue Statistics										
Inpatient Net Revenue per [	Discharge	\$18,818	\$19,469	0.97	\$17,278	1.09	\$12,524	1.50	\$22,158	0.85
Inpatient Net Revenue per [	Day	\$2,215	\$3,859	0.57	\$3,301	0.67	\$2,770	0.80	\$2,303	0.96
Outpatient Net Revenue per	r Visit	\$1,375	\$875	1.57	\$1,111	1.24	\$766	1.80	\$1,324	1.04
Income Stat	ement	:	A	ssets		:	Liabi	lities & Fun	d Balances	
Gross Patient Revenue (GPR)	\$211,129,318	Cash & Ca	sh Equivalents		\$114,393,76	S5 Curre	nt Liabilities		\$3	3,355,577
Less Deductions	\$112,922,018		t Receivables		\$9,162,55		Term Debt			\$0
Net Patient Revenue	\$98,207,300	Other Rece			\$5,598,61		Liabilities			\$853,102
Plus Other Revenue	\$2,769,093	:			. ,		total			1,208,679
Total Revenue	\$100,976,393	Land, Build	lings & Equipme	nt (Net)	\$19,844,58	37				
Less Expenses	\$79,989,295	Other Asse		. ,	\$35,648,09		tricted Fund B	alance	\$180	0,438,929
Non-Operating Gains/Losses	\$2,907,371	:					cted Fund Bal	ance		\$0
Net Income	\$23,894,469	Total Asset	S		\$184,647,60	8 Total	Liabilities & Fu	ind Balance	\$184	1,647,608

135 Tomah Health 501 Gopher Drive Tomah, WI 54660 608-372-2181

Fiscal Year: Type:

Control:

10/01 to 09/30

Other Not-For-Profit

GMS Critical Access Hospital

County: Analysis Area: Monroe Southwestern (5B)

/olume	Group:	4

000-372-2101			Contro	UI. U	)IIL	ı					
			All GMS Ho	ospitals	Analysis 5B	Area	Volume G 4	roup	FY 2023	vs. 2022	
Selected Utilization Statistics		FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio	
Occupancy Rate (%)											
Adult Medical-Surgical		38.4%	61.5%	0.62	47.2%	0.81	42.9%	0.90	46.1%	0.83	
Obstetrics		27.3%	41.1%	0.67	53.6%	0.03	20.5%	1.33	31.0%	0.88	
Pediatrics		0.0%	67.0%	N/A	32.3%	N/A	0.0%	N/A	0.0%	N/A	
Total Hospital		35.6%	61.6%	0.58	51.9%	0.69	39.2%	0.91	42.3%	0.84	
Average Census (Patients)											
Adult Medical-Surgical		5.8	24.9	0.23	17.2	0.33	9.2	0.62	6.9	0.83	
Obstetrics		1.4	5.0	0.27	4.4	0.31	1.1	1.23	1.5	0.88	
Pediatrics		0.0	1.7	N/A	0.6	N/A	0.0	N/A	0.0	N/A	
Total Hospital		7.1	44.9	0.16	28.6	0.25	12.6	0.57	8.5	0.84	
Average Length of Stay (Days)											
Adult Medical-Surgical		3.8	4.5	0.83	3.7	1.03	3.7	1.01	4.0	0.95	
Obstetrics		2.1	2.4	0.85	2.0	1.03	2.0	1.02	2.0	1.01	
Pediatrics		0.0	3.8	N/A	2.4	N/A	2.0	N/A	0.0	N/A	
Total Hospital		3.3	4.9	0.68	4.2	0.78	3.8	0.87	3.4	0.97	
Surgical Operations											
Inpatient		180	989	0.18	840	0.21	224	0.81	174	1.03	
Outpatient		1,075	4,208	0.26	3,492	0.31	2,033	0.53	898	1.20	
Inpatient as % of All Surgeries	•	14.3%	19.0%	0.75	19.4%	0.74	9.9%	1.45	16.2%	0.88	
Outpatient Visits											
Non-Emergency Visits		40,766	131,799	0.31	137,645	0.30	77,115	0.53	34,782	1.17	
Emergency Visits		21,610	16,822	1.28	15,585	1.39	11,550	1.87	21,136	1.02	
Full-Time Equivalents (FTEs)											
Administrators		0.0	17.5	N/A	13.0	N/A	10.6	N/A	0.0	N/A	
Nurses, Licensed		169.5	232.9	0.73	152.9	1.11	97.4	1.74	143.5	1.18	
Ancillary Nursing Personnel		40.1	42.6	0.94	23.1	1.73	15.0	2.68	26.7	1.50	
All Other Personnel		285.0	453.0	0.63	424.9	0.67	210.0	1.36	253.3	1.13	
Total FTEs		494.6	746.0	0.66	613.9	0.81	333.0	1.49	423.5	1.17	
FTEs per 100 Patient Census (A	(djusted										
Administrators		0.0	12.3	N/A	7.6	N/A	15.0	N/A	0.0	N/A	
Nurses, Licensed		255.2	163.8	1.56	89.3	2.86	138.1	1.85	251.8	1.01	
Ancillary Nursing Personnel		60.4	30.0	2.02	13.5	4.47	21.2	2.84	46.9	1.29	
All Other Personnel		429.1	318.6	1.35	248.3	1.73	297.9	1.44	444.6	0.97	
Total FTEs		744.7	524.6	1.42	358.8	2.08	472.2	1.58	743.3	1.00	
Total Hospital:		Contract with:			care-certified Sv				n Nursery:		
Beds Set Up & Staffed	20	Health Maintenance	Voo		verage Beds Us	ed	5	Bassii		5	
Discharges	790	Organization (HMO	) Yes		ischarges		17	Total I		239	
Inpatient Days	2,600	Preferred Provider		In	patient Days		187	Newb	orn Days	410	
		: " (556)	Yes								

Yes

Organization (PPO)

# 135 Tomah Health

Tomah, WI 54660

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	09/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	2	15	556	2,101	38.4%	5.8	3.8
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	5	241	499	27.3%	1.4	2.1
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	5	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0_	0_	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		N	lumber	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Fu	ull-Time	Part-Time	FTE
Administrators/Assistant Administrators	0	0	0.0	Surgical Personnel		6	1	8.0
Physicians & Dentists	3	0	3.0	Radiological Services Personnel		8	5	15.0
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		6	1	7.6
Dental Hygienists	0	0	0.0	Occupational Therapists		3	0	3.0
Registered Nurses	73	58	150.6	Occupational Therapy Assistants/Aides		1	0	1.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		10	3	13.9
Licensed Practical Nurses	2	2	3.9	Physical Therapy Assistants/Aides		1	1	2.4
Ancillary Nursing Personnel	9	26	40.1	Recreational Therapists		0	0	0.0
Physician Assistants	1	2	2.4	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	5	9	15.1	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		3	2	6.6
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		15	22	36.1
Health Info Mgmt-Administrators/Technicians	10	0	10.0	All Other Personnel		95	35	140.7
Pharmacy Personnel	6	2	8.7					
Clinical Laboratory Personnel	13	6	20.3		Total	272	179	494.6

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 135 Tomah Health

Tomah, WI 54660			All GMS Hos	spitals	Analysis Are	ea	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	5B Value	Ratio	4 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$71,236,146	41.4%	48.2%	0.86	47.0%	0.88	47.9%	0.86	40.1%	1.03
Medical Assistance	\$28,576,609	16.6%	14.2%	1.17	10.2%	1.63	13.8%	1.20	15.5%	1.07
Commercial	\$52,760,642	30.6%	32.4%	0.95	34.4%	0.89	33.5%	0.91	35.2%	0.87
All Other	\$19,661,286	11.4%	5.2%	2.18	8.4%	1.35	4.8%	2.39	9.3%	1.23
Deductions as % of Total Gro										
Medicare	\$41,628,791	24.2%	37.1%	0.65	34.0%	0.71	33.7%	0.72	24.6%	0.98
Medical Assistance	\$18,884,592	11.0%	11.2%	0.98	8.1%	1.35	10.5%	1.04	9.7%	1.13
Commercial	\$14,112,572	8.2%	14.9%	0.55	15.7%	0.52	14.1%	0.58	9.3%	0.88
Charity Care	\$564,898	0.3%	0.7%	0.45	1.1%	0.30	0.6%	0.54	0.5%	0.67
Bad Debt	\$2,856,838	1.7%	0.8%	1.96	0.9%	1.84	1.0%	1.60	1.5%	1.11
All Other	\$12,998,157	7.5%	3.1%	2.41	6.3%	1.20	2.9%	2.58	5.6%	1.35
Total Deductions	\$91,045,848	52.9%	67.9%	0.78	66.1%	0.80	62.8%	0.84	51.2%	1.03
Other Revenue & Net Gains of										
Other Revenue as % of Total		0.9%	6.4%	0.15	22.5%	0.04	6.2%	0.15	2.1%	0.45
Net Gains/Losses as % of N	let Income	38.8%	11.1%	3.51	110.0%	0.35	28.7%	1.35	N/A	N/A
Expenses as % of Total Expe										
Salary/Fringe Benefits	\$37,656,300	47.7%	41.6%	1.15	54.1%	0.88	47.2%	1.01	47.4%	1.01
Supplies & Services	\$33,480,282	42.4%	52.7%	0.81	41.9%	1.01	46.1%	0.92	42.1%	1.01
Capital Component	\$7,743,688	9.8%	5.7%	1.71	4.0%	2.46	6.7%	1.47	10.5%	0.94
Fiscal Statistics										
Operating Margin (%)		3.8%	6.4%	0.59	-0.2%	N/A	6.7%	0.56	4.1%	0.91
Total Hospital Net Income (9	%)	6.0%	7.1%	0.84	2.0%	3.00	9.1%	0.66	1.7%	3.44
Return on Equity (%)	,	4.0%	3.1%	1.31	1.6%	2.47	4.6%	0.87	1.1%	3.79
Current Ratio		6.1	2.9	2.11	31.1	0.19	14.3	0.42	6.4	0.94
Days in Net Patient Account	s Receivable	44.6	85.9	0.52	60.3	0.74	49.3	0.90	52.4	0.85
Average Payment Period		30.8	125.5	0.25	10.3	3.00	35.0	0.88	34.4	0.90
Equity Financing (%)		64.0%	57.8%	1.11	87.7%	0.73	57.4%	1.12	61.7%	1.04
Long-Term Debt to Equity R	atio	0.5	0.4	1.24	0.1	8.69	0.1	3.79	0.5	0.90
Times Interest Earned		5.3	12.0	0.44	12.7	0.42	16.7	0.32	2.1	2.58
Total Asset Turnover		0.7	0.4	1.52	0.8	0.82	0.5	1.32	0.6	1.05
Average Age of Plant (Years	s)	4.4	19.6	0.22	10.0	0.44	11.3	0.39	3.8	1.16
Increase (Decrease) Total N	let Patient Revenue	9.1%	3.9%	2.30	-2.2%	N/A	3.0%	3.04	8.0%	1.13
Outpatient Gross Revenue (	(% of Total GPR)	89.3%	67.6%	1.32	82.8%	1.08	82.2%	1.09	85.1%	1.05
Net Revenue Statistics										
Inpatient Net Revenue per D	Discharge	\$15,202	\$19,469	0.78	\$19,060	0.80	\$12,086	1.26	\$16,576	0.92
Inpatient Net Revenue per D	Day	\$4,435	\$3,859	1.15	\$4,078	1.09	\$3,093	1.43	\$4,794	0.93
Outpatient Net Revenue per	Visit	\$1,150	\$875	1.31	\$880	1.31	\$740	1.55	\$1,100	1.05
Income Stat	ement		As	sets		:	Liabili	ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$172,234,683	Cash & Ca	sh Equivalents		\$25,357,331	Curre	nt Liabilities		\$6	6,143,430
Less Deductions	\$91,045,848		t Receivables		\$9,916,775	Long-	Term Debt			9,116,593
Net Patient Revenue	\$81,188,835	Other Rece			\$0		Liabilities			\$0
Plus Other Revenue	\$769,909	:			, -		ototal		\$45	5,260,023
Total Revenue	\$81,958,744	Land, Build	lings & Equipmen	nt (Net)	\$55,499,384	:			,	
Less Expenses	\$78,880,270	Other Asse		` '	\$35,111,775	Unres	stricted Fund Ba	lance	\$80	),625,242
Non-Operating Gains/Losses	\$1,953,286						icted Fund Bala	nce		3,705,288
Net Income	\$5,031,760	Total Asset	s		\$125,885,265	Total	Liabilities & Fun	d Balance		5,885,265
	, , , , , , , , , , , , , , , , , , , ,				, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			_	,	. ,

## 136 Aspirus Tomahawk Hospital

401 West Mohawk Drive Tomahawk, WI 54487 715-453-7700 Fiscal Year: Type:

07/01 to 06/30 GMS

Critical Access Hospital

County: Analysis Area: Lincoln

alysis Area: North Central (6)

Volume Group:

715-453-7700	Control: Other Not-For-Profit								
		All GMS Ho		Analysis		Volume G	roup	FY 2023 vs.	2022
				6		1			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	22.9%	61.5%	0.37	56.9%	0.40	13.7%	1.67	25.0%	0.92
Obstetrics	0.0%	41.1%	N/A	33.7%	N/A	0.0%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	64.1%	N/A	95.3%	N/A	0.0%	N/A
Total Hospital	22.9%	61.6%	0.37	51.1%	0.45	19.0%	1.21	25.0%	0.92
Average Census (Patients)									
Adult Medical-Surgical	2.8	24.9	0.11	14.9	0.19	1.7	1.63	3.0	0.92
Obstetrics	0.0	5.0	N/A	3.0	N/A	0.0	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	2.6	N/A	0.3	N/A	0.0	N/A
Total Hospital	2.8	44.9	0.06	28.6	0.10	2.5	1.11	3.0	0.92
Average Length of Stay (Days)									
Adult Medical-Surgical	4.5	4.5	0.99	4.7	0.97	3.5	1.30	5.3	0.86
Obstetrics	0.0	2.4	N/A	2.4	N/A	0.0	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	4.1	N/A	3.2	N/A	0.0	N/A
Total Hospital	4.5	4.9	0.94	4.1	1.10	4.4	1.03	5.3	0.86
Surgical Operations									
Inpatient	0	989	N/A	1,050	N/A	63	N/A	0	N/A
Outpatient	0	4,208	N/A	4,075	N/A	1,640	N/A	0	N/A
Inpatient as % of All Surgeries	0.0%	19.0%	N/A	20.5%	N/A	3.7%	N/A	0.0%	N/A
Outpatient Visits									
Non-Emergency Visits	19,488	131,799	0.15	89,194	0.22	15,186	1.28	20,580	0.95
Emergency Visits	4,751	16,822	0.28	12,167	0.39	3,910	1.21	4,021	1.18
Full-Time Equivalents (FTEs)									
Administrators	3.5	17.5	0.20	21.2	0.17	1.9	1.88	4.0	0.88
Nurses, Licensed	16.4	232.9	0.07	219.5	0.07	31.3	0.52	19.4	0.85
Ancillary Nursing Personnel	3.2	42.6	0.07	62.9	0.05	6.3	0.50	3.9	0.81
All Other Personnel	25.4	453.0	0.06	424.5	0.06	60.7	0.42	33.9	0.75
Total FTEs	48.5	746.0	0.07	728.1	0.07	100.2	0.48	61.2	0.79
FTEs per 100 Patient Census (Adjusted)									
Administrators	21.2	12.3	1.73	16.3	1.30	12.8	1.65	19.0	1.11
Nurses, Licensed	98.6	163.8	0.60	168.3	0.59	213.7	0.46	92.2	1.07
Ancillary Nursing Personnel	19.0	30.0	0.63	48.2	0.39	43.1	0.44	18.4	1.03
All Other Personnel	152.7	318.6	0.48	325.5	0.47	414.9	0.37	161.5	0.95
Total FTEs	291.4	524.6	0.56	558.3	0.52	684.6	0.43	291.2	1.00

iotai Hospitai:	
Beds Set Up & Staffed	12
Discharges	221
Inpatient Days	1,004

Contract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

Medicare-certified Swing Beds:
Average Beds Used
Yes
Discharges
Inpatient Days
Yes

Newborn Nursery:
2 Bassinets
39 Total Births
481 Newborn Days

0

0

0

# **136 Aspirus Tomahawk Hospital** Tomahawk, WI 54487

,		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	12	222	1,004	22.9%	2.8	4.5
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	3	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	F	-ull-Time	Part-Time	FTE
Administrators/Assistant Administrators	0	11	3.5	Surgical Personnel		0	0	0.0
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		4	2	5.3
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		0	0	0.0
Dental Hygienists	0	0	0.0	Occupational Therapists		1	2	2.0
Registered Nurses	12	6	16.4	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		0	1	0.4
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		0	1	0.3
Ancillary Nursing Personnel	2	2	3.2	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		1	1	1.6
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		4	5	5.9
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		6	11	8.8
Pharmacy Personnel	0	0	0.0					
Clinical Laboratory Personnel	1	0	1.0		Total	31	44	48.5

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 136 Aspirus Tomahawk Hospital

Tomahawk, WI 54487	••		All GMS Ho	spitals	Analysis Are	ea	Volume Gr	oup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	6 Value	Ratio	1 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$18,094,530	57.4%	48.2%	1.19	51.9%	1.11	44.4%	1.29	56.1%	1.02
Medical Assistance	\$3,951,860	12.5%	14.2%	0.88	13.6%	0.92	14.1%	0.89	12.1%	1.04
Commercial	\$7,261,671	23.0%	32.4%	0.71	28.8%	0.80	37.2%	0.62	25.5%	0.90
All Other	\$2,217,916	7.0%	5.2%	1.35	5.7%	1.23	4.3%	1.65	6.3%	1.12
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$11,300,753	35.8%	37.1%	0.97	38.3%	0.94	25.2%	1.42	29.8%	1.20
Medical Assistance	\$2,695,922	8.6%	11.2%	0.76	10.8%	0.79	10.0%	0.86	7.9%	1.08
Commercial	\$1,749,905	5.6%	14.9%	0.37	10.2%	0.55	12.1%	0.46	6.8%	0.81
Charity Care	\$229,943	0.7%	0.7%	1.00	0.5%	1.52	0.3%	2.18	1.0%	0.71
Bad Debt	\$166,887	0.5%	0.8%	0.62	0.7%	0.79	0.8%	0.64	1.3%	0.41
All Other	\$1,895,881	6.0%	3.1%	1.92	3.7%	1.62	3.5%	1.74	4.6%	1.31
Total Deductions	\$18,039,291	57.2%	67.9%	0.84	64.1%	0.89	51.9%	1.10	51.5%	1.11
Other Revenue & Net Gains o		<del> </del>							9	
Other Revenue as % of Tota		0.7%	6.4%	0.12	3.3%	0.23	3.9%	0.19	2.5%	0.30
Net Gains/Losses as % of N		0.0%	11.1%	N/A	43.0%	N/A	5.4%	N/A	0.0%	N/A
Expenses as % of Total Expe						: : : :				
Salary/Fringe Benefits	\$6,719,487	48.8%	41.6%	1.17	38.8%	1.26	47.1%	1.04	51.5%	0.95
Supplies & Services	\$5,815,649	42.2%	52.7%	0.80	56.2%	0.75	43.9%	0.96	42.0%	1.01
Capital Component	\$1,238,749	9.0%	5.7%	1.57	4.9%	1.83	9.0%	1.00	6.5%	1.38
Fiscal Statistics	ψ1,200,7401	3.070			<del></del>			!		
Operating Margin (%)		-1.4%	6.4%	N/A	1.4%	N/A	7.7%	N/A	13.6%	N/A
Total Hospital Net Income (9	%)	-1.4%	7.1%	N/A	2.5%	N/A	8.1%	N/A	13.6%	N/A
Return on Equity (%)	,o)	-1.4%	3.1%	N/A	0.6%	N/A	8.5%	N/A	15.9%	N/A
Current Ratio		1.8	2.9	0.64	1.0	1.76	2.4	0.76	2.6	0.71
Days in Net Patient Account	s Receivable	46.3	85.9	0.54	174.2	0.27	60.0	0.77	59.2	0.78
Average Payment Period	3 Necervable	26.7	125.5	0.34	378.0	0.07	45.4	0.77	27.0	0.70
Equity Financing (%)		16.6%	57.8%	0.21	34.7%	0.48	37.9%	0.44	23.0%	0.33
Long-Term Debt to Equity R	atio	4.6	0.4	11.66	1.1	4.02	1.0	4.44	3.0	1.51
Times Interest Earned	allo	0.4	12.0	0.03	5.7	0.07	7.3	0.05	10.4	0.04
Total Asset Turnover		1.1	0.4	2.46	0.2	4.76	1.0	1.01	1.2	0.04
Average Age of Plant (Years	•1	1.3	19.6	0.07	39.8	0.03	5.6	0.24	0.9	1.44
Increase (Decrease) Total N		-3.5%	3.9%	N/A	3.0%	0.03 N/A	7.6%	0.2 <del>4</del> N/A	6.8%	N/A
							I			
Outpatient Gross Revenue ( Net Revenue Statistics	% of Iolai GPR)	83.5%	67.6%	1.24	73.4%	1.14	83.4%	1.00	85.7%	0.97
	Nigoborgo	¢7.007	¢40.460	0.36	¢46 040	0.44	¢20.257	0.25	<b>¢</b> 0 E60	0.74
Inpatient Net Revenue per D		\$7,087 \$1,199	\$19,469	0.36	\$16,243	0.44	\$20,257	0.35	\$9,569	0.74
Inpatient Net Revenue per D		. ,	\$3,859	0.31	\$3,215	0.37	\$3,306	0.36	\$1,460	0.82
Outpatient Net Revenue per		\$487	\$875	0.56	\$1,234	0.39	\$992	0.49	\$581	0.84
Income State				sets				ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$31,525,977		sh Equivalents		\$450		ent Liabilities			\$944,084
Less Deductions	\$18,039,291		Receivables		\$1,709,258	, –	-Term Debt		\$9	9,830,149
Net Patient Revenue	\$13,486,686	Other Rece	eivables		-\$2,585		Liabilities			\$0
Plus Other Revenue	\$101,111				<b>.</b>	Sub	ototal		\$10	0,774,233
Total Revenue	\$13,587,798		lings & Equipmer	nt (Net)	\$11,195,432					
Less Expenses	\$13,773,885	Other Asse	ets		\$23,450		stricted Fund Ba		\$2	2,151,774
Non-Operating Gains/Losses	\$0	:					icted Fund Balaı			\$0
Net Income	-\$186,087	Total Asset	S		\$12,926,005	Total	Liabilities & Fun	d Balance	\$12	2,926,007

### 137 Aurora Medical Center Manitowoc County

5000 Memorial Drive Two Rivers, WI 54241

920-794-5000

Fiscal Year: 01/01 to 12/31

Type: GMS

Control:

General Medical & Surgical Other Not-For-Profit

County: Manitowoc

Analysis Area: Northeastern (4)

Vol

lume	Group:	5
	-	

		All GMS Hospitals		Analysis Area		Volume Group		FY 2023 vs.	2022
				4		5			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	28.8%	61.5%	0.47	54.9%	0.52	54.8%	0.53	22.8%	1.26
Obstetrics	33.9%	41.1%	0.83	36.7%	0.06	34.5%	0.98	29.2%	1.16
Pediatrics	0.0%	67.0%	N/A	19.4%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	35.2%	61.6%	0.57	53.2%	0.66	59.6%	0.59	31.5%	1.12
Average Census (Patients)									
Adult Medical-Surgical	7.2	24.9	0.29	24.8	0.29	15.8	0.45	8.7	0.83
Obstetrics	2.0	5.0	0.41	4.3	0.47	2.9	0.69	1.8	1.16
Pediatrics	0.0	1.7	N/A	0.4	N/A	0.0	N/A	0.0	N/A
Total Hospital	17.3	44.9	0.38	44.4	0.39	29.6	0.58	19.6	0.88
Average Length of Stay (Days)									
Adult Medical-Surgical	3.5	4.5	0.77	4.0	0.86	4.2	0.84	3.8	0.91
Obstetrics	1.8	2.4	0.73	2.4	0.74	2.3	0.76	2.0	0.87
Pediatrics	0.0	3.8	N/A	2.9	N/A	0.0	N/A	0.0	N/A
Total Hospital	3.1	4.9	0.64	4.3	0.73	4.4	0.71	3.6	0.88
Surgical Operations									
Inpatient	348	989	0.35	829	0.42	409	0.85	356	0.98
Outpatient	3,426	4,208	0.81	6,019	0.57	2,735	1.25	3,251	1.05
Inpatient as % of All Surgeries	9.2%	19.0%	0.48	12.1%	0.76	13.0%	0.71	9.9%	0.93
Outpatient Visits									
Non-Emergency Visits	86,963	131,799	0.66	197,548	0.44	92,528	0.94	81,030	1.07
Emergency Visits	15,404	16,822	0.92	18,660	0.83	17,976	0.86	14,885	1.03
Full-Time Equivalents (FTEs)									
Administrators	6.0	17.5	0.34	19.4	0.31	12.7	0.47	7.0	0.86
Nurses, Licensed	121.1	232.9	0.52	276.2	0.44	137.2	0.88	112.8	1.07
Ancillary Nursing Personnel	26.3	42.6	0.62	44.0	0.60	29.9	0.88	27.3	0.96
All Other Personnel	197.8	453.0	0.44	479.5	0.41	239.1	0.83	175.9	1.12
Total FTEs	351.2	746.0	0.47	819.1	0.43	418.9	0.84	323.0	1.09
FTEs per 100 Patient Census (Adjusted)									
Administrators	6.8	12.3	0.55	10.2	0.67	10.9	0.62	6.9	0.98
Nurses, Licensed	137.2	163.8	0.84	144.4	0.95	117.7	1.17	111.4	1.23
Ancillary Nursing Personnel	29.8	30.0	0.99	23.0	1.29	25.6	1.16	27.0	1.10
All Other Personnel	223.9	318.6	0.70	250.7	0.89	205.0	1.09	173.7	1.29
Total FTEs	397.7	524.6	0.76	428.2	0.93	359.2	1.11	318.9	1.25
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	Nursery:	

Beds Set Up & Staffed 49 Discharges 2,023 Inpatient Days 6,298

Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

Yes

Yes

Average Beds Used 0 7 Bassinets Discharges **Total Births** 410 0 Inpatient Days 0 Newborn Days 640

# 137 Aurora Medical Center Manitowoc County

Two Rivers, WI 54241

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	25	754	2,629	28.8%	7.2	3.5
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	6	421	743	33.9%	2.0	1.8
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	6	136	486	22.2%	1.3	3.6
Step-Down (Special Care)	1	12	683	2,440	55.7%	6.7	3.6
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	F	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	6	0	6.0	Surgical Personnel		14	3	14.9
Physicians & Dentists	3	11	4.9	Radiological Services Personnel		15	5	18.3
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		6	2	6.7
Dental Hygienists	0	0	0.0	Occupational Therapists		1	2	1.9
Registered Nurses	90	43	110.5	Occupational Therapy Assistants/Aides		0	1	0.8
Certified Nurse Midwives	0	0	0.0	Physical Therapists		0	1	0.6
Licensed Practical Nurses	3	3	3.7	Physical Therapy Assistants/Aides		2	1	2.9
Ancillary Nursing Personnel	24	22	26.3	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		1	1	1.6
Nurse Practitioners	1	0	1.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	6	1	6.0	Social Workers		2	0	2.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		15	18	21.9
Health Info Mgmt-Administrators/Technicians	3	0	3.0	All Other Personnel		65	51	87.8
Pharmacy Personnel	6	1	6.6					
Clinical Laboratory Personnel	17	2	17.0		Total	287	168	351.2

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

### 137 Aurora Medical Center Manitowoc County

<b>137 Aurora Medical Center Man</b> Two Rivers, WI 54241	·		All GMS Ho	spitals	Analysis Are	a	Volume G	Group	FY 2023 vs. 2022	
					4		5	·		
Selected Financial Statistics		FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Rati
Gross Revenue as % of Total		4- 00/			40.00/					
Medicare	\$158,242,348	47.2%	48.2%	0.98	48.2%	0.98	51.3%	0.92	46.2%	1.0
Medical Assistance	\$47,618,338	14.2%	14.2%	1.00	12.5%	1.14	15.3%	0.93	14.3%	0.9
Commercial	\$108,814,579	32.4%	32.4%	1.00	33.9%	0.96	29.5%	1.10	33.7%	0.9
All Other	\$20,698,349;	6.2%	5.2%	1.18	5.4%	1.13	3.8%	1.62	5.8%	1.0
Deductions as % of Total Gro		22.424								
Medicare	\$127,713,099	38.1%	37.1%	1.03	37.4%	1.02	39.7%	0.96	36.8%	1.0
Medical Assistance	\$40,019,628	11.9%	11.2%	1.07	10.1%	1.18	12.1%	0.99	11.7%	1.0
Commercial	\$50,353,700	15.0%	14.9%	1.01	15.8%	0.95	13.1%	1.14	15.1%	0.9
Charity Care	\$2,850,019	0.8%	0.7%	1.16	0.5%	1.60	0.8%	1.04	0.9%	0.9
Bad Debt	\$3,115,648	0.9%	0.8%	1.10	0.8%	1.19	1.2%	0.78	0.8%	1.1
All Other	\$10,786,569	3.2%	3.1%	1.03	3.5%	0.91	2.2%	1.44	3.4%	0.9
Total Deductions	\$234,838,663	70.0%	67.9%	1.03	68.2%	1.03	69.2%	1.01	68.8%	1.0
Other Revenue & Net Gains o										
Other Revenue as % of Tota		1.3%	6.4%	0.20	3.6%	0.35	3.8%	0.33	0.3%	3.7
Net Gains/Losses as % of N	et Income	0.4%	11.1%	0.04	14.6%	0.03	15.2%	0.03	N/A	N/
<b>Expenses as % of Total Exper</b>	nses									
Salary/Fringe Benefits	\$29,774,914	38.9%	41.6%	0.94	43.1%	0.90	40.1%	0.97	38.3%	1.0
Supplies & Services	\$41,788,703	54.6%	52.7%	1.04	50.8%	1.08	54.4%	1.00	54.9%	0.9
Capital Component	\$4,994,164	6.5%	5.7%	1.14	6.2%	1.06	5.5%	1.19	6.8%	0.9
Fiscal Statistics										
Operating Margin (%)		24.8%	6.4%	3.90	10.1%	2.45	5.0%	4.99	22.6%	1.1
Total Hospital Net Income (%	<b>%</b> )	24.9%	7.1%	3.50	11.6%	2.14	5.8%	4.28	22.6%	1.1
Return on Equity (%)		7.8%	3.1%	2.54	7.9%	0.98	2.3%	3.36	7.0%	1.1
Current Ratio		47.9	2.9	16.66	6.2	7.75	2.8	17.10	42.9	1.1
Days in Net Patient Accounts	s Receivable	53.1	85.9	0.62	54.4	0.98	86.5	0.61	56.8	0.9
Average Payment Period		31.3	125.5	0.25	44.2	0.71	128.9	0.24	34.0	0.9
Equity Financing (%)		97.8%	57.8%	1.69	79.9%	1.22	62.5%	1.56	94.8%	1.0
Long-Term Debt to Equity Ra	atio	0.0	0.4	0.00	0.1	0.00	0.3	0.00	0.0	0.4
Times Interest Earned		51.1	12.0	4.25	18.0	2.85	12.9	3.95	36.7	1.3
Total Asset Turnover		0.3	0.4	0.73	0.7	0.47	0.4	0.79	0.3	1.0
Average Age of Plant (Years	(;	13.0	19.6	0.67	11.5	1.14	21.5	0.61	12.7	1.0
Increase (Decrease) Total N		4.5%	3.9%	1.15	3.8%	1.20	0.2%	23.66	0.4%	12.2
Outpatient Gross Revenue (		81.1%	67.6%	1.20	75.5%	1.07	74.2%	1.09	79.9%	1.0
Net Revenue Statistics										
Inpatient Net Revenue per D	Discharge	\$13,217	\$19,469	0.68	\$14,714	0.90	\$12,524	1.06	\$13,237	1.0
Inpatient Net Revenue per D		\$4,385	\$3,859	1.14	\$3,218	1.36	\$2,770	1.58	\$3,572	1.2
Outpatient Net Revenue per	,	\$751	\$875	0.86	\$732	1.03	\$766	0.98	\$751	1.0
Income State			•	sets	¥ -	1			d Balances	
Gross Patient Revenue (GPR)	\$335,373,615	Cash & Ca	sh Equivalents	3613	\$282,673,021	Curre	nt Liabilities	iities & i uii		6,252,56
less Deductions	\$234,838,663		t Receivables		\$14,638,944		Term Debt		Ψ	\$42,03
Net Patient Revenue	\$100,534,952	,								\$899,60
Plus Other Revenue	\$1,297,546						Other Liabilities			7,194,20
Total Revenue	\$1,297,546 \$101,832,498				\$24,828,195	Subtotal		Ф	1,134,20	
ess Expenses	\$76,557,781				\$4,346,189			¢240	9,302,10	
	\$76,557,781				φ <del>4</del> ,3 <del>4</del> 0,109	9 Unrestricted Fund Balance Restricted Fund Balance			φυι	
Non-Operating Gains/Losses		Total Assat	•		¢226 406 245				<b>#20</b>	\$ 6 406 21
Net Income	\$25,375,720	Total Asset	.5		\$326,496,315	iotal	Liabilities & Fur	nu balance	\$326	6,496,31

#### 138 Vernon Memorial Healthcare

507 S Main Street Viroqua, WI 54665 608-637-2101 Fiscal Year: Type:

Control:

10/01 to 09/30

GMS Critical Access Hospital

Other Not-For-Profit

County: Vernon

Analysis Area: Southwestern (5B)

Volume Group: 4

		All GMS Ho	spitals	Analysis <i>i</i> 5B	Area	Volume G 4	roup	FY 2023 vs.	. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	29.4%	61.5%	0.48	47.2%	0.62	42.9%	0.69	38.0%	0.77
Obstetrics	14.3%	41.1%	0.35	53.6%	0.01	20.5%	0.70	10.0%	1.43
Pediatrics	0.0%	67.0%	N/A	32.3%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	26.4%	61.6%	0.43	51.9%	0.51	39.2%	0.67	32.4%	0.81
Average Census (Patients)									
Adult Medical-Surgical	5.9	24.9	0.24	17.2	0.34	9.2	0.64	7.6	0.77
Obstetrics	0.7	5.0	0.14	4.4	0.16	1.1	0.64	0.5	1.43
Pediatrics	0.0	1.7	N/A	0.6	N/A	0.0	N/A	0.0	N/A
Total Hospital	6.6	44.9	0.15	28.6	0.23	12.6	0.52	8.1	0.81
Average Length of Stay (Days)									
Adult Medical-Surgical	3.4	4.5	0.74	3.7	0.92	3.7	0.90	3.4	0.98
Obstetrics	2.3	2.4	0.94	2.0	1.13	2.0	1.12	1.9	1.20
Pediatrics	0.0	3.8	N/A	2.4	N/A	2.0	N/A	0.0	N/A
Total Hospital	3.2	4.9	0.67	4.2	0.77	3.8	0.86	3.3	0.97
Surgical Operations									
Inpatient	134	989	0.14	840	0.16	224	0.60	243	0.55
Outpatient	1,845	4,208	0.44	3,492	0.53	2,033	0.91	1,270	1.45
Inpatient as % of All Surgeries	6.8%	19.0%	0.36	19.4%	0.35	9.9%	0.68	16.1%	0.42
Outpatient Visits									
Non-Emergency Visits	124,706	131,799	0.95	137,645	0.91	77,115	1.62	123,789	1.01
Emergency Visits	8,164	16,822	0.49	15,585	0.52	11,550	0.71	7,733	1.06
Full-Time Equivalents (FTEs)									
Administrators	26.2	17.5	1.50	13.0	2.02	10.6	2.47	19.9	1.32
Nurses, Licensed	86.3	232.9	0.37	152.9	0.56	97.4	0.89	85.0	1.02
Ancillary Nursing Personnel	13.1	42.6	0.31	23.1	0.56	15.0	0.87	13.6	0.96
All Other Personnel	242.6	453.0	0.54	424.9	0.57	210.0	1.15	247.8	0.98
Total FTEs	368.1	746.0	0.49	613.9	0.60	333.0	1.11	366.2	1.01
FTEs per 100 Patient Census (Adjusted)									
Administrators	38.9	12.3	3.17	7.6	5.13	15.0	2.59	38.0	1.02
Nurses, Licensed	128.3	163.8	0.78	89.3	1.44	138.1	0.93	162.8	0.79
Ancillary Nursing Personnel	19.4	30.0	0.65	13.5	1.43	21.2	0.91	26.0	0.75
All Other Personnel	360.8	318.6	1.13	248.3	1.45	297.9	1.21	474.6	0.76
Total FTEs	547.5	524.6	1.04	358.8	1.53	472.2	1.16	701.4	0.78
Total Hospital: C	ontract with:		Medi	care-certified Sv	wing Beds:		Newborn	Nursery:	

Fotal Hospital:

Beds Set Up & Staffed 25
Discharges 741
Inpatient Days 2,407

ontract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

Yes Medicare-certified Swin
Average Beds Used
Discharges
Inpatient Days
Yes

Newborn Nursery:
3 Bassinets 4
11 Total Births 117
84 Newborn Days 230

## 138 Vernon Memorial Healthcare

Viroqua, WI 54665

, ,		Beds Set Up				Average	Average	
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay	
Inpatient Service Area	Service*	09/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)	
General Medical-Surgical								
Adult Medical-Surgical, Acute	1	20	639	2,146	29.4%	5.9	3.4	
Orthopedic	2	0	0	0	0.0%	0.0	0.0	
Rehabilitation & Physical Medicine	5	0	0	0	0.0%	0.0	0.0	
Hospice	2	0	0	0	0.0%	0.0	0.0	
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0	
Other Acute	5	0	0	0	0.0%	0.0	0.0	
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0	
Obstetrics	1	5	115	261	14.3%	0.7	2.3	
Psychiatric	5	0	0	0	0.0%	0.0	0.0	
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0	
ICU/CCU								
Medical-Surgical Intensive Care	5	0	0	0	0.0%	0.0	0.0	
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0	
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0	
Burn Care	5	0	0	0	0.0%	0.0	0.0	
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0	
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0	
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0	
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0	
Subacute care	5	0	0	0	0.0%	0.0	0.0	
Other inpatient	5	0	0	0	0.0%	0.0	0.0	

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	26	1	26.2	Surgical Personnel		4	1	4.7
Physicians & Dentists	8	9	13.3	Radiological Services Personnel		10	1	10.7
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		3	2	4.6
Dental Hygienists	0	0	0.0	Occupational Therapists		3	5	4.6
Registered Nurses	50	42	76.4	Occupational Therapy Assistants/Aides		2	2	3.7
Certified Nurse Midwives	0	0	0.0	Physical Therapists		10	2	10.1
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		7	0	7.0
Ancillary Nursing Personnel	9	10	13.1	Recreational Therapists		0	0	0.0
Physician Assistants	4	5	7.7	Dietitians & Nutritionists		2	0	2.0
Nurse Practitioners	4	4	6.8	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	3	1	3.1	Social Workers		2	0	2.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		56	14	64.7
Health Info Mgmt-Administrators/Technicians	9	1	9.5	All Other Personnel		49	33	65.1
Pharmacy Personnel	5	3	6.8					
Clinical Laboratory Personnel	9	9	13.8		Total	286	148	368.1

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

## 138 Vernon Memorial Healthcare

Viroqua, WI 54665			All GMS Ho	spitals	Analysis Are	a	Volume G	roup	FY 2023 v	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	5B Value	Ratio	4 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total G	ross Patient Revenue									
Medicare	\$91,726,317	54.8%	48.2%	1.14	47.0%	1.17	47.9%	1.14	54.1%	1.01
Medical Assistance	\$18,871,520	11.3%	14.2%	0.79	10.2%	1.11	13.8%	0.81	11.4%	0.99
Commercial	\$52,511,659	31.4%	32.4%	0.97	34.4%	0.91	33.5%	0.94	32.1%	0.98
All Other	\$4,281,173	2.6%	5.2%	0.49	8.4%	0.30	4.8%	0.54	2.4%	1.07
Deductions as % of Total Gross										
Medicare	\$56,386,129	33.7%	37.1%	0.91	34.0%	0.99	33.7%	1.00	34.6%	0.97
Medical Assistance	\$12,969,705	7.7%	11.2%	0.69	8.1%	0.95	10.5%	0.74	7.2%	1.08
Commercial	\$22,358,403	13.4%	14.9%	0.90	15.7%	0.85	14.1%	0.95	12.8%	1.04
Charity Care	\$1,949,317	1.2%	0.7%	1.60	1.1%	1.07	0.6%	1.90	1.0%	1.15
Bad Debt	\$1,613,146	1.0%	0.8%	1.14	0.9%	1.07	1.0%	0.93	0.5%	1.76
All Other	\$359,954	0.2%	3.1%	0.07	6.3%	0.03	2.9%	0.07	0.6%	0.34
Total Deductions	\$95,636,654	57.1%	67.9%	0.84	66.1%	0.86	62.8%	0.91	56.8%	1.01
Other Revenue & Net Gains or I	Losses									
Other Revenue as % of Total I	Revenue	13.3%	6.4%	2.08	22.5%	0.59	6.2%	2.13	14.3%	0.93
Net Gains/Losses as % of Net	Income	54.4%	11.1%	4.91	110.0%	0.49	28.7%	1.89	N/A	N/A
<b>Expenses as % of Total Expens</b>	es									
Salary/Fringe Benefits	\$43,034,439	54.9%	41.6%	1.32	54.1%	1.01	47.2%	1.16	53.1%	1.03
Supplies & Services	\$30,111,406	38.4%	52.7%	0.73	41.9%	0.92	46.1%	0.83	39.2%	0.98
Capital Component	\$5,301,288	6.8%	5.7%	1.18	4.0%	1.70	6.7%	1.01	7.7%	0.88
Fiscal Statistics										
Operating Margin (%)		5.2%	6.4%	0.82	-0.2%	N/A	6.7%	0.78	7.9%	0.67
Total Hospital Net Income (%)		10.8%	7.1%	1.52	2.0%	5.39	9.1%	1.18	0.0%	337.60
Return on Equity (%)		7.7%	3.1%	2.53	1.6%	4.79	4.6%	1.68	0.0%	397.88
Current Ratio		4.6	2.9	1.61	31.1	0.15	14.3	0.32	3.2	1.43
Days in Net Patient Accounts	Receivable	39.7	85.9	0.46	60.3	0.66	49.3	0.81	36.5	1.09
Average Payment Period		38.7	125.5	0.31	10.3	3.76	35.0	1.11	71.0	0.55
Equity Financing (%)		81.4%	57.8%	1.41	87.7%	0.93	57.4%	1.42	75.8%	1.07
Long-Term Debt to Equity Rati	io	0.1	0.4	0.32	0.1	2.26	0.1	0.99	0.2	0.84
Times Interest Earned		16.8	12.0	1.40	12.7	1.32	16.7	1.01	1.0	16.21
Total Asset Turnover		0.7	0.4	1.58	0.8	0.86	0.5	1.37	0.7	1.02
Average Age of Plant (Years)		13.1	19.6	0.67	10.0	1.31	11.3	1.16	12.0	1.08
Increase (Decrease) Total Net	Patient Revenue	6.5%	3.9%	1.65	-2.2%	N/A	3.0%	2.19	-1.0%	N/A
Outpatient Gross Revenue (%		90.2%	67.6%	1.34	82.8%	1.09	82.2%	1.10	84.8%	1.06
Net Revenue Statistics										
Inpatient Net Revenue per Dis	scharge	\$13,411	\$19,469	0.69	\$19,060	0.70	\$12,086	1.11	\$15,875	0.84
Inpatient Net Revenue per Da		\$4,089	\$3,859	1.06	\$4,078	1.00	\$3,093	1.32	\$4,655	0.88
Outpatient Net Revenue per V	/isit	\$475	\$875	0.54	\$880	0.54	\$740	0.64	\$408	1.16
Income Staten	nent	:	As	sets		:	Liabili	ities & Fun	d Balances	
Gross Patient Revenue (GPR)	\$167,390,669	Cash & Ca	sh Equivalents		\$16,520,435	Curre	nt Liabilities			7,842,147
Less Deductions	\$95,636,654		Receivables		\$7,799,199		Term Debt			2,558,257
Net Patient Revenue	\$71,754,015	Other Rece			\$246,869	, 0	Liabilities			2,315,953
Plus Other Revenue	\$11,016,611	2000			Ψ2 10,000					2,716,357
Total Revenue	\$82,770,624				\$36,892,408	Subtotal		ΨΖ	_, ,	
Less Expenses	\$78,447,133				\$60,824,506	·		\$90	9,567,060	
Non-Operating Gains/Losses	\$5,150,926				Ψ00,0 <u>2</u> 1,000		icted Fund Bala		ΨΟ	\$0,007,000 \$0
Net Income	\$9,474,417	Total Asset	s		\$122,283,417		Liabilities & Fun		\$12	2,283,417
Not moone	ψυ,+14,411	TOTAL ASSET	3		Ψ122,200, <del>4</del> 17	iolai	LIGDIIIII G X I UII	id Dalalice	ΨΙΖ	_,ZUU, <del>4</del> 17

## 139 Watertown Regional Medical Center

125 Hospital Drive Watertown, WI 53098 920-261-4210 Fiscal Year: 01/01 to 12/31

Type: GMS

General Medical & Surgical

County: E Analysis Area: S

Dodge Southern (1)

Volume Group: 5

Control: Corporation

		All GMS H	ospitals	Analysis 1	Area	Volume G 5	roup	FY 2023 v	/s. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	40.4%	61.5%	0.66	59.9%	0.67	54.8%	0.74	39.6%	1.02
Obstetrics	13.5%	41.1%	0.33	39.5%	0.03	34.5%	0.39	10.9%	1.24
Pediatrics	0.0%	67.0%	N/A	66.9%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	44.5%	61.6%	0.72	61.8%	0.72	59.6%	0.75	41.7%	1.07
Average Census (Patients)									
Adult Medical-Surgical	14.1	24.9	0.57	26.8	0.53	15.8	0.89	13.9	1.02
Obstetrics	1.4	5.0	0.27	4.5	0.30	2.9	0.46	1.1	1.24
Pediatrics	0.0	1.7	N/A	2.8	N/A	0.0	N/A	0.0	N/A
Total Hospital	27.2	44.9	0.60	55.6	0.49	29.6	0.92	26.7	1.02
Average Length of Stay (Days)									
Adult Medical-Surgical	2.9	4.5	0.64	4.5	0.64	4.2	0.70	3.0	0.97
Obstetrics	3.0	2.4	1.24	2.6	1.16	2.3	1.29	2.4	1.24
Pediatrics	0.0	3.8	N/A	4.6	N/A	0.0	N/A	0.0	N/A
Total Hospital	4.1	4.9	0.85	5.1	0.81	4.4	0.94	4.1	1.01
Surgical Operations									
Inpatient	454	989	0.46	948	0.48	409	1.11	425	1.07
Outpatient	3,510	4,208	0.83	4,423	0.79	2,735	1.28	3,520	1.00
Inpatient as % of All Surgeries	11.5%	19.0%	0.60	17.6%	0.65	13.0%	0.88	10.8%	1.06
Outpatient Visits									
Non-Emergency Visits	64,800	131,799	0.49	185,542	0.35	92,528	0.70	65,541	0.99
Emergency Visits	13,725	16,822	0.82	18,373	0.75	17,976	0.76	14,083	0.97
Full-Time Equivalents (FTEs)									
Administrators	24.0	17.5	1.37	18.2	1.32	12.7	1.89	31.0	0.77
Nurses, Licensed	157.5	232.9	0.68	281.6	0.56	137.2	1.15	107.3	1.47
Ancillary Nursing Personnel	64.7	42.6	1.52	39.5	1.64	29.9	2.16	30.6	2.12
All Other Personnel	281.4	453.0	0.62	649.6	0.43	239.1	1.18	331.0	0.85
Total FTEs	527.6	746.0	0.71	989.0	0.53	418.9	1.26	499.9	1.06
FTEs per 100 Patient Census (Adjusted)									
Administrators	22.3	12.3	1.81	11.4	1.95	10.9	2.04	29.1	0.77
Nurses, Licensed	146.1	163.8	0.89	176.3	0.83	117.7	1.24	100.7	1.45
Ancillary Nursing Personnel	60.0	30.0	2.00	24.8	2.42	25.6	2.34	28.7	2.09
All Other Personnel	261.1	318.6	0.82	406.7	0.64	205.0	1.27	310.6	0.84
Total FTEs	489.5	524.6	0.93	619.1	0.79	359.2	1.36	469.1	1.04
Total Hospital:	Contract with:		Medicare-certified Swing Beds: Newborn Nu				•		
Beds Set Up & Staffed 61	Health Maintenance	Voo		verage Beds Us	ed	0	Bassi		11
Discharges 2.410	One and and in a fill of the	o\ res		licabargas		26	Total	Dirtho	100

Beds Set Up & Staffed 61
Discharges 2,410
Inpatient Days 9,910

ntract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

Yes Yes dicare-certified Swing Beds: Average Beds Used Discharges Inpatient Days Newborn Nursery:
0 Bassinets
26 Total Births
104 Newborn Days

11 180 396

# 139 Watertown Regional Medical Center Watertown, WI 53098

,		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	35	1,787	5,163	40.4%	14.1	2.9
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	4	0	9	11	0.0%	0.0	1.2
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	10	165	494	13.5%	1.4	3.0
Psychiatric	1	10	254	3,586	98.2%	9.8	14.1
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	4	89	656	44.9%	1.8	7.4
Step-Down (Special Care)	4	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	4	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	4	0	0	0	0.0%	0.0	0.0
Other inpatient	5	2	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	24	0	24.0	Surgical Personnel		6	0	6.0
Physicians & Dentists	14	4	17.5	Radiological Services Personnel		5	1	5.9
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		1	2	2.8
Dental Hygienists	0	0	0.0	Occupational Therapists		2	2	3.8
Registered Nurses	113	31	138.8	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		6	7	11.4
Licensed Practical Nurses	6	2	7.8	Physical Therapy Assistants/Aides		1	0	1.0
Ancillary Nursing Personnel	56	12	64.7	Recreational Therapists		1	0	1.0
Physician Assistants	6	1	6.9	Dietitians & Nutritionists		0	3	2.6
Nurse Practitioners	10	1	10.9	Psychologists		1	0	1.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		1	0	1.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		14	13	25.6
Health Info Mgmt-Administrators/Technicians	3	0	3.0	All Other Personnel		102	43	140.2
Pharmacy Personnel	7	4	10.2					
Clinical Laboratory Personnel	4	5	8.0		Total	406	143	527.6

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

## 139 Watertown Regional Medical Center

Watertown, WI 53098			All GMS Hos	spitals	Analysis Are	ea	Volume G	roup	FY 2023 vs. 2022	
Selected Financial Statistics		FY 2023	Value	Ratio	1 Value	Ratio	5 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$160,562,343	48.4%	48.2%	1.00	43.0%	1.13	51.3%	0.94	50.4%	0.96
Medical Assistance	\$37,358,251	11.3%	14.2%	0.79	12.2%	0.93	15.3%	0.73	11.3%	0.99
Commercial	\$118,142,652	35.6%	32.4%	1.10	35.7%	1.00	29.5%	1.21	34.0%	1.04
All Other	\$15,977,948	4.8%	5.2%	0.92	9.2%	0.52	3.8%	1.26	4.2%	1.15
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$131,594,090	39.6%	37.1%	1.07	33.3%	1.19	39.7%	1.00	38.8%	1.02
Medical Assistance	\$33,882,120	10.2%	11.2%	0.91	9.7%	1.05	12.1%	0.84	10.0%	1.02
Commercial	\$46,721,167	14.1%	14.9%	0.94	17.9%	0.79	13.1%	1.07	13.8%	1.02
Charity Care	\$939,746	0.3%	0.7%	0.39	0.6%	0.46	0.8%	0.35	0.1%	3.37
Bad Debt	\$4,290,276	1.3%	0.8%	1.52	0.9%	1.41	1.2%	1.09	1.6%	0.83
All Other	\$9,587,334	2.9%	3.1%	0.92	5.1%	0.57	2.2%	1.29	3.2%	0.90
Total Deductions	\$227,014,733	68.4%	67.9%	1.01	67.5%	1.01	69.2%	0.99	67.4%	1.01
Other Revenue & Net Gains o										
Other Revenue as % of Tota		1.8%	6.4%	0.29	3.6%	0.51	3.8%	0.48	3.2%	0.57
Net Gains/Losses as % of N	et Income	16.2%	11.1%	1.47	53.3%	0.30	15.2%	1.07	623.1%	0.03
Expenses as % of Total Exper	nses									
Salary/Fringe Benefits	\$52,272,453	50.2%	41.6%	1.21	45.0%	1.12	40.1%	1.25	50.1%	1.00
Supplies & Services	\$45,890,335	44.1%	52.7%	0.84	48.7%	0.91	54.4%	0.81	44.3%	1.00
Capital Component	\$5,975,539	5.7%	5.7%	1.00	6.4%	0.90	5.5%	1.05	5.6%	1.02
Fiscal Statistics										
Operating Margin (%)		2.7%	6.4%	0.42	3.7%	0.71	5.0%	0.54	2.9%	0.91
Total Hospital Net Income (9	<b>%</b> )	3.2%	7.1%	0.45	7.7%	0.41	5.8%	0.54	-0.6%	N/A
Return on Equity (%)	,	3.8%	3.1%	1.26	3.8%	1.01	2.3%	1.66	-0.8%	N/A
Current Ratio		4.3	2.9	1.49	3.0	1.41	2.8	1.53	4.4	0.97
Days in Net Patient Account	s Receivable	50.8	85.9	0.59	65.9	0.77	86.5	0.59	55.3	0.92
Average Payment Period		35.3	125.5	0.28	98.2	0.36	128.9	0.27	26.3	1.34
Equity Financing (%)		84.9%	57.8%	1.47	50.5%	1.68	62.5%	1.36	90.0%	0.94
Long-Term Debt to Equity R	atio	0.1	0.4	0.13	0.4	0.12	0.3	0.16	0.0	5.11
Times Interest Earned		0.0	12.0	N/A	9.1	N/A	12.9	N/A	0.0	N/A
Total Asset Turnover		1.2	0.4	2.82	0.5	2.53	0.4	3.06	1.4	0.88
Average Age of Plant (Years	(;	5.1	19.6	0.26	15.8	0.32	21.5	0.24	3.7	1.39
Increase (Decrease) Total N		1.2%	3.9%	0.30	7.9%	0.15	0.2%	6.24	-3.4%	N/A
Outpatient Gross Revenue (		74.8%	67.6%	1.11	64.7%	1.16	74.2%	1.01	73.7%	1.02
Net Revenue Statistics										
Inpatient Net Revenue per D	Discharge	\$8,371	\$19,469	0.43	\$21,761	0.38	\$12,524	0.67	\$9,598	0.87
Inpatient Net Revenue per D		\$2,036	\$3,859	0.53	\$4,214	0.48	\$2,770	0.74	\$2,241	0.91
Outpatient Net Revenue per	Visit	\$1,132	\$875	1.29	\$819	1.38	\$766	1.48	\$1,073	1.06
Income State	ement	:	As	sets		:	Liabili	ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$332,041,195	Cash & Ca	sh Equivalents		\$637,291	Curre	nt Liabilities		\$9	9,621,150
Less Deductions	\$227,014,733		t Receivables		\$14,606,876		Term Debt			3,769,219
Net Patient Revenue	\$105,026,462	Other Rece			\$0		Liabilities		,	\$0
Plus Other Revenue	\$1,966,883	3			, -		total		\$13	3,390,369
Total Revenue	\$106,993,344				\$45,579,833				,	, , ,
Less Expenses	\$104,138,327				\$27,939,824	•		\$75	5,373,454	
Non-Operating Gains/Losses	\$553,399						icted Fund Bala		,	\$0
Net Income	\$3,408,416	Total Asset	S		\$88,763,824	Total	Liabilities & Fun	d Balance	\$88	3,763,823
	<i>+</i> 2, 12 <b>0</b> , 11 <b>0</b>				, , , <b></b>				400	,,

# 330 Ascension Wisconsin Hospital - Waukesha

2325 Fox Run Boulevard, Suite 100

Waukesha, WI 53188

262-732-3865

Fiscal Year: Type:

Control:

01/01 to 12/31

Corporation

GMS General Medical & Surgical County: Analysis Area:

Waukesha Southeastern (2A)

Volume Group:

			All GMS Ho	spitals	Analysis Area		Volume G	roup	FY 2023	3 vs.
					2A		1			
Selected Utilization Statistics		FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY	Ratio
Occupancy Rate (%)										
Adult Medical-Surgical		8.3%	61.5%	0.14	63.8%	0.13	13.7%	0.61	0.0%	N/A
Obstetrics		0.0%	41.1%	N/A	44.7%	N/A	0.0%	N/A	0.0%	N/A
Pediatrics		0.0%	67.0%	N/A	0.0%	N/A	95.3%	N/A	0.0%	N/A
Total Hospital		8.3%	61.6%	0.14	63.4%	0.13	19.0%	0.44	0.0%	N/A
Average Census (Patients)										
Adult Medical-Surgical		0.7	24.9	0.03	22.9	0.03	1.7	0.39	0.0	N/A
Obstetrics		0.0	5.0	N/A	5.1	N/A	0.0	N/A	0.0	N/A
Pediatrics		0.0	1.7	N/A	0.0	N/A	0.3	N/A	0.0	N/A
Total Hospital		0.7	44.9	0.01	42.7	0.02	2.5	0.27	0.0	N/A
Average Length of Stay (Days)										
Adult Medical-Surgical		1.7	4.5	0.38	4.3	0.39	3.5	0.49	0.0	N/A
Obstetrics		0.0	2.4	N/A	2.3	N/A	0.0	N/A	0.0	N/A
Pediatrics		0.0	3.8	N/A	0.0	N/A	3.2	N/A	0.0	N/A
Total Hospital		1.7	4.9	0.35	4.5	0.38	4.4	0.39	0.0	N/A
Surgical Operations										
Inpatient		0	989	N/A	1,038	N/A	63	N/A	0	N/A
Outpatient		0	4,208	N/A	4,019	N/A	1,640	N/A	0	N/A
Inpatient as % of All Surgeries		0.0%	19.0%	N/A	20.5%	N/A	3.7%	N/A	0.0%	N/A
Outpatient Visits										
Non-Emergency Visits		92	131,799	0.00	117,094	0.00	15,186	0.01	0	N/A
Emergency Visits		3,074	16,822	0.18	18,746	0.16	3,910	0.79	0	N/A
Full-Time Equivalents (FTEs)										
Administrators		0.0	17.5	N/A	14.2	N/A	1.9	N/A	0.0	N/A
Nurses, Licensed		7.6	232.9	0.03	188.0	0.04	31.3	0.24	0.0	N/A
Ancillary Nursing Personnel		0.0	42.6	N/A	37.4	N/A	6.3	N/A	0.0	N/A
All Other Personnel		16.8	453.0	0.04	333.2	0.05	60.7	0.28	0.0	N/A
Total FTEs		24.4	746.0	0.03	572.8	0.04	100.2	0.24	0.0	N/A
FTEs per 100 Patient Census (Ac	ljusted)		10.0		40.4	<b>.</b>	40.0	N1/A	0.0	<b>N1/A</b>
Administrators		0.0	12.3	N/A	10.1	N/A	12.8	N/A	0.0	N/A
Nurses, Licensed		127.0	163.8	0.78	134.3	0.95	213.7	0.59	0.0	N/A
Ancillary Nursing Personnel		0.0	30.0	N/A	26.7	N/A	43.1	N/A	0.0	N/A
All Other Personnel		279.3	318.6	0.88	238.0	1.17	414.9	0.67	0.0	N/A
Total FTEs		406.3	524.6	0.77	409.2	0.99	684.6	0.59	0.0	N/A
Total Hospital:	•	Contract with:	Medicare-certified Swing Beds: Newborn Nu		•	•				
Beds Set Up & Staffed	8	Health Maintenance	Yes		verage Beds Use	ed	0	Bassir		0
Discharges	142	Organization (HMO)	103		ischarges		0	Total E		0
Inpatient Days	243	Preferred Provider		Ir	npatient Days		0	Newbo	orn Days	0

Yes

Organization (PPO)

# 330 Ascension Wisconsin Hospital - Waukesha

Waukesha, WI 53188

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	8	142	243	8.3%	0.7	1.7
Orthopedic	5	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	5	0	0	0	0.0%	0.0	0.0
Hospice	5	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	5	0	0	0	0.0%	0.0	0.0
Obstetrics	5	0	0	0	0.0%	0.0	0.0
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	5	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5_	0	0_	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	0	0	0.0	Surgical Personnel		0	0	0.0
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		5	0	5.0
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		0	0	0.0
Dental Hygienists	0	0	0.0	Occupational Therapists		0	0	0.0
Registered Nurses	7	6	7.6	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		0	0	0.0
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		0	0	0.0
Ancillary Nursing Personnel	0	0	0.0	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		2	0	2.0
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		4	2	4.8
Pharmacy Personnel	0	1	0.3					
Clinical Laboratory Personnel	3	4	4.7		Total	21	13	24.4

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

### 330 Ascension Wisconsin Hospital - Waukesha

aukesha, WI 53188			All GMS Ho	spitals	Analysis Area		Volume G	roup	FY 2023 vs.	
selected Financial Statistics		FY 2023	Value	Ratio	2A Value	Ratio	1 Value	Ratio	FY	Rati
Gross Revenue as % of Total	Gross Patient Revenue	1 1 2020	value	italio	value	i (alio	value	Nauo	1 1	ivali
Medicare	\$4,126,704	28.9%	48.2%	0.60	53.0%	0.55	44.4%	0.65	0.0%	N/
Medical Assistance	\$4,577,873	32.1%	14.2%	2.26	11.4%	2.83	14.1%	2.27	0.0%	N/
Commercial	\$3,734,653	26.2%	32.4%	0.81	32.8%	0.80	37.2%	0.70	0.0%	N/
All Other	\$1,818,091;	12.8%	5.2%	2.44	2.8%	4.57	4.3%	2.99	0.0%	N/
Deductions as % of Total Gro				<del></del>	<del></del>					
Medicare	\$0	0.0%	37.1%	N/A	43.5%	N/A	25.2%	N/A	0.0%	N
Medical Assistance	\$0	0.0%	11.2%	N/A	9.4%	N/A	10.0%	N/A	0.0%	N
Commercial	\$0	0.0%	14.9%	N/A	15.9%	N/A	12.1%	N/A	0.0%	N
Charity Care	\$19,781	0.1%	0.7%	0.19	0.8%	0.17	0.3%	0.41	0.0%	N
Bad Debt	\$11,937	0.1%	0.8%	0.10	0.9%	0.09	0.8%	0.10	0.0%	N
All Other	\$11,016,544	77.3%	3.1%	24.67	1.8%	44.07	3.5%	22.37	0.0%	N
Total Deductions	\$11,048,262	77.5%	67.9%	1.14	72.2%	1.07	51.9%	1.49	0.0%	N
Other Revenue & Net Gains o						!		! ! !		! ?'
Other Revenue as % of Total		0.0%	6.4%	N/A	4.3%	N/A	3.9%	N/A	0.0%	N/
Net Gains/Losses as % of N		N/A	11.1%	N/A	N/A	N/A	5.4%	N/A	0.0%	N.
Expenses as % of Total Expe				! \$7// \$		!!!!				!
Salary/Fringe Benefits	\$2,710,582	40.0%	41.6%	0.96	38.8%	1.03	47.1%	0.85	0.0%	N
Supplies & Services	\$2,612,997	38.6%	52.7%	0.73	53.3%	0.72	43.9%	0.88	0.0%	N
Capital Component	\$1,445,250	21.4%	5.7%	3.72	7.9%	2.70	9.0%	2.38	0.0%	N
Fiscal Statistics	ψ1,445,2501	21.470			1.970	4.1.9	9.070	2.50		! !
Operating Margin (%)		-110.9%	6.4%	N/A	9.2%	N/A	7.7%	N/A	0.0%	N
Total Hospital Net Income (9	26)	-110.9%	7.1%	N/A	8.1%	N/A	8.1%	N/A	0.0%	N
Return on Equity (%)	70)	-33.3%	3.1%	N/A	4.9%	N/A	8.5%	N/A	0.0%	N
Current Ratio		0.8	2.9	0.26	12.4	0.06	2.4	0.31	0.070	N
Days in Net Patient Account	ts Receivable	58.4	85.9	0.20	50.4	1.16	60.0	0.97	0.0	N
Average Payment Period	3 Neceivable	104.7	125.5	0.83	31.3	3.34	45.4	2.31	0.0	N
Equity Financing (%)		0.0%	57.8%	0.03 N/A	85.9%	N/A	37.9%	N/A	0.0%	N
Long-Term Debt to Equity R	atio	0.0	0.4	N/A	0.1	N/A	1.0	N/A	0.070	N
Times Interest Earned	allo	0.0	12.0	N/A	8.8	N/A	7.3	N/A	0.0	N
Total Asset Turnover		0.0	0.4	0.70	0.6	0.49	7.3 1.0	0.29	0.0	N
Average Age of Plant (Years	-1	2.2	19.6	0.70	11.9	0.49	5.6	0.29	0.0	N
		4.3%	3.9%	1.09	0.8%	5.16	7.6%	0.59	0.0%	N
Increase (Decrease) Total N Outpatient Gross Revenue (		4.3% 89.0%			68.7%	1.29	83.4%	1.07	0.0% N/A	
Net Revenue Statistics	(% OI IOIAI GFK)	09.070	67.6%	1.32	00.7 70	1.29	03.470		IN/A	N
	Dischargo	¢4 091	¢10.460	0.21	¢14 600	0.28	\$20,257	0.20	\$0	N.
Inpatient Net Revenue per I Inpatient Net Revenue per I		\$4,081 \$2,405	\$19,469 \$3,859	0.21 0.62	\$14,690	0.28 0.75	\$3,306	0.20	\$0 \$0	N.
			\$3,839 \$875	0.02	\$3,206		\$3,300 \$992			N
Outpatient Net Revenue per		\$834		•	\$746	1.12		0.84	\$0	IN.
Income Stat				ssets	***			ities & Fund		
Gross Patient Revenue (GPR)	\$14,257,321		sh Equivalents		\$800		nt Liabilities		\$1	1,928,98
ess Deductions	\$11,048,262		Receivables		\$513,377		Term Debt		<i>*</i> · -	, , , , , ,
Net Patient Revenue	\$3,209,059	Other Rece	eivables		\$4,074		Liabilities			7,682,02
lus Other Revenue	\$0			( / <b>A</b>	<b>#</b> 040.000	Sub	total		\$19	9,611,0°
Total Revenue	\$3,209,059		lings & Equipmer	nt (Net)	\$210,063		<del></del>			
ess Expenses	\$6,768,829	Other Asse	ets		\$9,947,862		stricted Fund Ba		-\$8	3,934,83
lon-Operating Gains/Losses	\$113	1			\$10,676,176		icted Fund Bala Liabilities & Fur			9 0,676,17
Net Income	-\$3,559,657	Total Asset								

## 141 ProHealth Waukesha Memorial Hospital

725 American Avenue Waukesha, WI 53188 262Fiscal Year: Type:

10/01 to 09/30 GMS

County: Analysis Area: Waukesha Southeastern (2A)

General Medical & Surgical

Volume Group:

2-928-1000	Control:	Other Not-For-Profit
------------	----------	----------------------

202 020 1000		All GMS Ho		Analysis	Analysis Area		roup	FY 2023 vs. 2022	
				2A		7			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	72.2%	61.5%	1.18	63.8%	1.13	75.8%	0.95	70.8%	1.02
Obstetrics	61.4%	41.1%	1.50	44.7%	0.40	51.5%	1.19	62.5%	0.98
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	55.6%	N/A	0.0%	N/A
Total Hospital	62.2%	61.6%	1.01	63.4%	0.98	70.4%	0.88	67.2%	0.93
Average Census (Patients)									
Adult Medical-Surgical	67.2	24.9	2.70	22.9	2.93	100.5	0.67	78.6	0.85
Obstetrics	17.8	5.0	3.56	5.1	3.50	13.4	1.33	18.7	0.95
Pediatrics	0.0	1.7	N/A	0.0	N/A	4.8	N/A	0.0	N/A
Total Hospital	160.6	44.9	3.58	42.7	3.76	190.9	0.84	188.8	0.85
Average Length of Stay (Days)									
Adult Medical-Surgical	5.1	4.5	1.12	4.3	1.17	4.8	1.05	5.7	0.89
Obstetrics	2.2	2.4	0.89	2.3	0.93	2.5	0.86	2.2	0.98
Pediatrics	0.0	3.8	N/A	0.0	N/A	4.2	N/A	0.0	N/A
Total Hospital	4.7	4.9	0.97	4.5	1.06	5.2	0.91	5.6	0.85
Surgical Operations									
Inpatient	2,300	989	2.33	1,038	2.22	3,644	0.63	2,247	1.02
Outpatient	4,916	4,208	1.17	4,019	1.22	11,922	0.41	5,171	0.95
Inpatient as % of All Surgeries	31.9%	19.0%	1.67	20.5%	1.55	23.4%	1.36	30.3%	1.05
Outpatient Visits									
Non-Emergency Visits	301,496	131,799	2.29	117,094	2.57	419,931	0.72	298,107	1.01
Emergency Visits	49,608	16,822	2.95	18,746	2.65	42,605	1.16	46,988	1.06
Full-Time Equivalents (FTEs)					4.00				
Administrators	14.5	17.5	0.83	14.2	1.02	59.1	0.25	15.5	0.94
Nurses, Licensed	489.8	232.9	2.10	188.0	2.61	886.0	0.55	479.8	1.02
Ancillary Nursing Personnel	107.2	42.6	2.52	37.4	2.87	175.9	0.61	97.1	1.10
All Other Personnel	871.1	453.0	1.92	333.2	2.61	1,728.4	0.50	845.6	1.03
Total FTEs	1,482.6	746.0	1.99	572.8	2.59	2,849.5	0.52	1,438.0	1.03
FTEs per 100 Patient Census (Adjusted)									
Administrators	3.0	12.3	0.24	10.1	0.30	11.2	0.27	3.1	0.97
Nurses, Licensed	101.6	163.8	0.62	134.3	0.76	167.8	0.61	96.1	1.06
Ancillary Nursing Personnel	22.2	30.0	0.74	26.7	0.83	33.3	0.67	19.5	1.14
All Other Personnel	180.7	318.6	0.57	238.0	0.76	327.4	0.55	169.4	1.07
Total FTEs	307.5	524.6	0.59	409.2	0.75	539.8	0.57	288.1	1.07
Total Hospital:	Contract with:			care-certified S			Newborn	•	
Beds Set Up & Staffed 258	Health Maintenance	V		erage Beds Us	ed	0	Bassii		15
Discharges 12,394	Organization (HMC	)) Yes	Di	scharges		0	Total I	Births 1,	548

Discharges 12,394 Inpatient Days 58,606

Organization (HMO) Preferred Provider Organization (PPO)

Yes

Discharges Inpatient Days

Total Births 1,548 0 0 Newborn Days 2,383

# 141 ProHealth Waukesha Memorial Hospital

Waukesha, WI 53188

•		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	09/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	2	93	4,828	24,523	72.2%	67.2	5.1
Orthopedic	2	31	1,572	8,303	73.4%	22.7	5.3
Rehabilitation & Physical Medicine	4	0	0	0	0.0%	0.0	0.0
Hospice	3	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	2	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	2	29	3,010	6,502	61.4%	17.8	2.2
Psychiatric	2	11	417	2,173	54.1%	6.0	5.2
Alcoholism/chemical dependency	2	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	5	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	2	24	429	2,038	23.3%	5.6	4.8
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	2	15	149	2,229	40.7%	6.1	15.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	55	2,814	12,838	64.0%	35.2	4.6

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	14	1	14.5	Surgical Personnel	29	9	32.3
Physicians & Dentists	0	0	0.0	Radiological Services Personnel	58	42	71.8
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	18	21	23.2
Dental Hygienists	0	0	0.0	Occupational Therapists	11	9	15.1
Registered Nurses	358	262	470.9	Occupational Therapy Assistants/Aides	0	1	0.6
Certified Nurse Midwives	0	0	0.0	Physical Therapists	28	33	43.3
Licensed Practical Nurses	14	7	17.9	Physical Therapy Assistants/Aides	2	0	2.0
Ancillary Nursing Personnel	51	176	107.2	Recreational Therapists	0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists	8	6	9.8
Nurse Practitioners	0	0	0.0	Psychologists	0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers	1	0	1.0
Clinical Nurse Specialists	1	0	1.0	All Other Health Professionals	200	155	258.4
Health Info Mgmt-Administrators/Technicians	3	0	3.0	All Other Personnel	221	163	278.9
Pharmacy Personnel	63	21	71.5				
Clinical Laboratory Personnel	25	28	35.3		Total 1,126	944	1,482.6

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 141 ProHealth Waukesha Memorial Hospital

Vaukesha, WI 53188	চাাa, १४। ৩১ । ০০		All GMS Ho	All GMS Hospitals		ea	Volume Group		FY 2023 vs. 2022	
Selected Financial Statistics		FY 2023	Value	Ratio	2A Value	Ratio	7 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$1,007,303,967	55.6%	48.2%	1.15	53.0%	1.05	48.7%	1.14	53.7%	1.0
Medical Assistance	\$145,376,996	8.0%	14.2%	0.56	11.4%	0.71	13.0%	0.62	7.9%	1.0
Commercial	\$646,876,519	35.7%	32.4%	1.10	32.8%	1.09	32.4%	1.10	37.7%	0.9
All Other	\$12,792,457	0.7%	5.2%	0.13	2.8%	0.25	5.9%	0.12	0.7%	1.0
Deductions as % of Total Gro										
Medicare	\$855,103,375	47.2%	37.1%	1.27	43.5%	1.08	38.0%	1.24	45.0%	1.0
Medical Assistance	\$123,417,746	6.8%	11.2%	0.61	9.4%	0.73	10.4%	0.65	6.7%	1.0
Commercial	\$330,920,276	18.3%	14.9%	1.22	15.9%	1.15	15.8%	1.15	18.5%	0.9
Charity Care	\$14,212,637	0.8%	0.7%	1.07	0.8%	0.95	0.8%	0.97	0.7%	1.0
Bad Debt	\$13,782,046	0.8%	0.8%	0.90	0.9%	0.85	0.8%	0.98	0.7%	1.0
All Other	\$615,864	0.0%	3.1%	0.01	1.8%	0.02	3.4%	0.01	0.0%	1.3
Total Deductions	\$1,338,051,944	73.8%	67.9%	1.09	72.2%	1.02	69.2%	1.07	71.7%	1.0
Other Revenue & Net Gains o		!	9,7,.9,7,0		! <del>F. F</del> . /	!		! ! ! ! !		! !
Other Revenue as % of Total		4.7%	6.4%	0.73	4.3%	1.09	7.4%	0.64	4.9%	0.9
Net Gains/Losses as % of N		36.7%	11.1%	3.31	N/A	N/A	7.6%	4.85	0.0%	806.7
Expenses as % of Total Expe		90.1 ./				: 7//		! ! ! • •		
Salary/Fringe Benefits	\$172,180,747	34.7%	41.6%	0.83	38.8%	0.89	40.0%	0.87	32.0%	1.0
Supplies & Services	\$277,863,151;	55.9%	52.7%	1.06	53.3%	1.05	54.9%	1.02	58.2%	0.9
Capital Component	\$46,643,898	9.4%	5.7%	1.63	7.9%	1.19	5.1%	1.85	9.8%	0.9
Fiscal Statistics	ψτο,0το,0σοι	9.7.70				!.!	9. 1./9	! . 0		
Operating Margin (%)		0.2%	6.4%	0.03	9.2%	0.02	5.8%	0.03	7.6%	0.0
Total Hospital Net Income (9	%)	0.3%	7.1%	0.03	8.1%	0.02	6.3%	0.05	7.6%	0.0
Return on Equity (%)	70)	0.3%	3.1%	0.04	4.9%	0.05	4.7%	0.05	6.9%	0.0
Current Ratio		2.0	2.9	0.07	12.4	0.03	5.7	0.03	2.7	0.7
Days in Net Patient Account	e Possivable	59.7	85.9	0.71	50.4	1.18	57.7	1.03	51.8	1.1
Average Payment Period	s Neceivable	52.3	125.5	0.09	31.3	1.16	46.2	1.03	43.5	1.1
Equity Financing (%)		44.8%	57.8%	0.42	85.9%	0.52	72.7%	0.62	19.5%	2.3
	otio	1.0	0.4	2.43	0.1	16.29	0.2	4.83	2.2	0.4
Long-Term Debt to Equity R Times Interest Earned	allo	1.0			8.8	0.14	12.2		2.2 8.5	0.4
Total Asset Turnover		0.8	12.0	0.11				0.10		0.1
	.)	14.8	0.4 19.6	1.88 0.75	0.6 11.9	1.32 1.24	0.7 13.4	1.09	0.9	
Average Age of Plant (Years								1.10	12.7	1.1
Increase (Decrease) Total N		-10.2%	3.9%	N/A	0.8%	N/A	3.5%	N/A	3.0%	N/
Outpatient Gross Revenue (	% of Iolai GPR)	62.3%	67.6%	0.92	68.7%	0.91	62.1%	1.00	63.5%	0.9
Net Revenue Statistics	Nia ala anno	<b>645 550</b>	£40.400	0.00	<b>#44.000</b>	4.00	<b>#00.450</b>	0.70	¢47 740	0.0
Inpatient Net Revenue per D		\$15,550	\$19,469	0.80	\$14,690	1.06	\$22,156	0.70	\$17,718	0.8
Inpatient Net Revenue per D		\$2,902	\$3,859	0.75	\$3,206	0.91	\$4,083	0.71	\$3,307	0.8
Outpatient Net Revenue per		\$841	\$875	0.96	\$746	1.13	\$987	0.85	\$980	0.8
Income Stat				sets				ities & Fun	d Balances	
Gross Patient Revenue (GPR)	\$1,812,349,939		sh Equivalents		\$17,189,292		nt Liabilities			5,562,33
ess Deductions	\$1,338,051,944		Receivables		\$77,536,987		Term Debt			4,110,24
Net Patient Revenue	\$474,297,995	Other Rece	eivables		\$675,248		Liabilities			2,078,37
Plus Other Revenue	\$23,287,264					Sub	ototal		\$34	1,750,95
Total Revenue	\$497,585,259		lings & Equipmer	nt (Net)	\$465,631,811					
ess Expenses	\$496,687,796	Other Asse	ets		\$58,447,621		stricted Fund Ba			7,730,00
Non-Operating Gains/Losses	\$519,355	:					icted Fund Bala		\$	1,472,96
Net Income	\$1,416,818	Total Asset	•		\$619,480,959	Total	Liabilities & Fur	d Ralanco	¢61	9,480,95

# 142 ThedaCare Medical Center - Waupaca

800 Riverside Drive Waupaca, WI 54981 715-258-1000 Fiscal Year: Type:

Control:

01/01 to 12/31 GMS County: Analysis Area: Volume Group: Waupaca

Lake Winnebago (3)

Critical Access Hospital
Other Not-For-Profit

		All GMS Ho	ospitals	Analysis 3	Area	Volume Group 4		FY 2023 vs. 2022	
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	27.8%	61.5%	0.45	60.2%	0.46	42.9%	0.65	28.8%	0.97
Obstetrics	38.4%	41.1%	0.93	34.1%	0.02	20.5%	1.87	26.3%	1.46
Pediatrics	0.0%	67.0%	N/A	39.5%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	32.7%	61.6%	0.53	57.4%	0.57	39.2%	0.83	33.2%	0.98
Average Census (Patients)									
Adult Medical-Surgical	5.3	24.9	0.21	23.5	0.23	9.2	0.57	5.5	0.97
Obstetrics	0.8	5.0	0.15	4.7	0.16	1.1	0.69	0.5	1.46
Pediatrics	0.0	1.7	N/A	0.5	N/A	0.0	N/A	0.0	N/A
Total Hospital	8.2	44.9	0.18	34.4	0.24	12.6	0.65	8.3	0.98
Average Length of Stay (Days)									
Adult Medical-Surgical	3.2	4.5	0.69	4.0	0.78	3.7	0.84	3.4	0.92
Obstetrics	2.5	2.4	1.03	2.4	1.06	2.0	1.23	2.2	1.16
Pediatrics	0.0	3.8	N/A	3.3	N/A	2.0	N/A	0.0	N/A
Total Hospital	3.3	4.9	0.69	4.2	0.79	3.8	0.88	3.7	0.91
Surgical Operations									
Inpatient	77	989	0.08	966	0.08	224	0.34	59	1.31
Outpatient	2,035	4,208	0.48	5,983	0.34	2,033	1.00	1,766	1.15
Inpatient as % of All Surgeries	3.6%	19.0%	0.19	13.9%	0.26	9.9%	0.37	3.2%	1.13
Outpatient Visits									
Non-Emergency Visits	66,274	131,799	0.50	87,094	0.76	77,115	0.86	63,433	1.04
Emergency Visits	11,439	16,822	0.68	15,140	0.76	11,550	0.99	11,655	0.98
Full-Time Equivalents (FTEs)									
Administrators	4.0	17.5	0.23	11.2	0.36	10.6	0.38	3.0	1.33
Nurses, Licensed	58.7	232.9	0.25	165.8	0.35	97.4	0.60	57.0	1.03
Ancillary Nursing Personnel	0.0	42.6	N/A	14.8	N/A	15.0	N/A	2.9	0.00
All Other Personnel	110.0	453.0	0.24	252.7	0.44	210.0	0.52	118.0	0.93
Total FTEs	172.7	746.0	0.23	444.5	0.39	333.0	0.52	180.9	0.95
FTEs per 100 Patient Census (Adjusted)									
Administrators	5.9	12.3	0.48	9.5	0.62	15.0	0.39	4.6	1.29
Nurses, Licensed	86.6	163.8	0.53	140.0	0.62	138.1	0.63	86.8	1.00
Ancillary Nursing Personnel	0.0	30.0	N/A	12.5	N/A	21.2	N/A	4.4	0.00
All Other Personnel	162.2	318.6	0.51	213.4	0.76	297.9	0.54	179.6	0.90
Total FTEs	254.7	524.6	0.49	375.4	0.68	472.2	0.54	275.3	0.93
Total Hospital:	Contract with:	<u> </u>	Medicare-certified Swi			<u> </u>	Newborn	Nursery:	
Beds Set Up & Staffed 25	Health Maintenance	y Vec		verage Beds Us		1	Bassi		4

Beds Set Up & Staffed 25
Discharges 894
Inpatient Days 2,980

ntract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

Yes Yes dicare-certified Swing Beds: Average Beds Used Discharges Inpatient Days Newborn Nursery:
1 Bassinets
17 Total Births
198 Newborn Days

4 124 221

# 142 ThedaCare Medical Center - Waupaca

Waupaca, WI 54981

· · ·		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	19	612	1,930	27.8%	5.3	3.2
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	2	0	24	241	0.0%	0.7	10.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	2	112	280	38.4%	8.0	2.5
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	2	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	4	148	529	36.2%	1.4	3.6
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	F	ull-Time	Part-Time	FTE
Administrators/Assistant Administrators	4	0	4.0	Surgical Personnel		1	3	2.7
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		14	4	14.9
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		4	3	5.8
Dental Hygienists	0	0	0.0	Occupational Therapists		1	1	1.1
Registered Nurses	44	28	55.5	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		3	0	3.0
Licensed Practical Nurses	1	3	3.2	Physical Therapy Assistants/Aides		1	0	1.0
Ancillary Nursing Personnel	0	0	0.0	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	0	0.0
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		1	0	1.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		23	12	27.1
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		31	18	38.7
Pharmacy Personnel	7	1	7.5					
Clinical Laboratory Personnel	7	2	7.2		Total	142	75	172.7

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 142 ThedaCare Medical Center - Waupaca

142 ThedaCare Medical Center - Waupaca, WI 54981			All GMS Ho	spitals	Analysis Are	a	Volume G	roup	FY 2023 vs. 2022	
Selected Financial Statistics		FY 2023	Value	Ratio	3 Value	Ratio	4 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total G	ross Patient Revenue									
Medicare	\$68,439,376	49.5%	48.2%	1.03	49.9%	0.99	47.9%	1.03	51.0%	0.97
Medical Assistance	\$14,042,250	10.1%	14.2%	0.71	11.2%	0.90	13.8%	0.73	11.7%	0.86
Commercial	\$53,469,432	38.6%	32.4%	1.19	35.7%	1.08	33.5%	1.15	35.4%	1.09
All Other	\$2,420,628	1.7%	5.2%	0.33	3.1%	0.56	4.8%	0.37	1.8%	0.95
Deductions as % of Total Gross	s Patient Revenue									
Medicare	\$47,978,852	34.7%	37.1%	0.94	36.8%	0.94	33.7%	1.03	32.7%	1.06
Medical Assistance	\$10,725,969	7.8%	11.2%	0.69	8.8%	0.88	10.5%	0.74	8.5%	0.91
Commercial	\$22,346,291	16.1%	14.9%	1.08	16.3%	0.99	14.1%	1.15	15.5%	1.04
Charity Care	\$681,828	0.5%	0.7%	0.68	0.8%	0.64	0.6%	0.80	0.6%	0.76
Bad Debt	\$2,478,448	1.8%	0.8%	2.11	0.7%	2.41	1.0%	1.73	2.2%	0.83
All Other	\$1,011,645	0.7%	3.1%	0.23	1.8%	0.41	2.9%	0.25	0.8%	0.91
Total Deductions	\$85,223,033	61.6%	67.9%	0.91	65.2%	0.94	62.8%	0.98	60.2%	1.02
Other Revenue & Net Gains or										
Other Revenue as % of Total		0.8%	6.4%	0.12	2.4%	0.31	6.2%	0.12	4.3%	0.17
Net Gains/Losses as % of Ne		21.9%	11.1%	1.98	16.2%	1.35	28.7%	0.76	N/A	N/A
Expenses as % of Total Expens										
Salary/Fringe Benefits	\$20,984,049	45.1%	41.6%	1.08	38.2%	1.18	47.2%	0.96	43.1%	1.05
Supplies & Services	\$23,652,922	50.8%	52.7%	0.96	56.2%	0.90	46.1%	1.10	52.2%	0.97
Capital Component	\$1,928,589	4.1%	5.7%	0.72	5.6%	0.73	6.7%	0.62	4.7%	0.89
Fiscal Statistics		'.' .' .' .'		· · · · · · · · · · · · · · · · · · ·					! ``'	
Operating Margin (%)		13.0%	6.4%	2.05	11.1%	1.18	6.7%	1.96	8.0%	1.63
Total Hospital Net Income (%)	)	16.1%	7.1%	2.27	13.0%	1.24	9.1%	1.77	4.3%	3.74
Return on Equity (%)	1	15.1%	3.1%	4.93	9.2%	1.63	4.6%	3.27	4.4%	3.46
Current Ratio		78.5	2.9	27.34	27.3	2.87	14.3	5.50	-414.4	N/A
Days in Net Patient Accounts	Receivable	42.0	85.9	0.49	50.2	0.84	49.3	0.85	42.0	1.00
Average Payment Period	rtocorvable	4.2	125.5	0.03	13.9	0.30	35.0	0.12	-0.6	N/A
Equity Financing (%)		99.2%	57.8%	1.72	94.3%	1.05	57.4%	1.73	100.3%	0.99
Long-Term Debt to Equity Rat	rio	0.0	0.4	N/A	0.0	N/A	0.1	N/A	0.0	0.81
Times Interest Earned		0.0	12.0	N/A	761.1	N/A	16.7	N/A	0.0	N/A
Total Asset Turnover		0.9	0.4	2.11	0.7	1.29	0.5	1.83	1.1	0.86
Average Age of Plant (Years)		14.1	19.6	0.72	8.8	1.61	11.3	1.25	13.2	1.07
Increase (Decrease) Total Ne	t Datient Revenue	11.5%	3.9%	2.90	5.6%	2.04	3.0%	3.85	-2.8%	N/A
Outpatient Gross Revenue (%		86.8%	67.6%	1.28	71.7%	1.21	82.2%	1.06	87.5%	0.99
Net Revenue Statistics	or iolai Gi IV	00.070	07.070	1,40		!:4.!	02.270	1.00		0.55
Inpatient Net Revenue per Dis	scharge	\$7,151	\$19,469	0.37	\$13,116	0.55	\$12,086	0.59	\$6,926	1.03
Inpatient Net Revenue per Da		\$1,819	\$3,859	0.37	\$3,156	0.58	\$3,093	0.59	\$1,754	1.03
Outpatient Net Revenue per \		\$631	\$875	0.47	\$3,130 \$911	0.69	\$3,093 \$740	0.85	\$1,73 <del>4</del> \$592	1.04
		; <del>0001</del>	•	-	φσιι	:				1.07
Income Stater		01-0-0-		ssets	<b>#04.070.044</b>			ties & Fun	d Balances	<b>Ф</b> ГОО <b>7</b> ОГ
Gross Patient Revenue (GPR)	\$138,371,687		sh Equivalents		\$31,973,614		nt Liabilities			\$508,765
Less Deductions	\$85,223,033		t Receivables		\$6,109,109	, .	Term Debt			-\$53,450
Net Patient Revenue	\$53,148,654	Other Rece	eivables		\$0		Liabilities			\$0
Plus Other Revenue	\$403,768				<b>#40.000.001</b>	Sub	ototal			\$455,315
Total Revenue	\$53,552,419		•	nt (Net)	\$19,380,831	:			<u> </u>	0.070.445
Less Expenses	\$46,565,560				\$1,867,882	· · · · · · · · · · · · · · · · · · ·		\$58	8,876,119	
Non-Operating Gains/Losses	\$1,955,207				AEO 221 155		icted Fund Bala		4	\$0
Net Income	\$8,942,066	Total Asset	S		\$59,331,436	Iotal	Liabilities & Fun	d Balance	\$59	9,331,434

# 143 SSM Health Waupun Memorial Hospital

620 W Brown Street Waupun, WI 53963 920-324-5581 Fiscal Year: 01/01 to 12/31

Control:

Type: GMS

Critical Access Hospital
Religious Organization

County: Analysis Area:

Dodge Southern (1)

Volume Group: 3

		All GMS Hospitals		Analysis .	Area	Volume Group		FY 2023 vs.	2022
				1		3	-		
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	28.7%	61.5%	0.47	59.9%	0.48	32.8%	0.87	32.3%	0.89
Obstetrics	30.0%	41.1%	0.73	39.5%	0.03	18.9%	1.58	20.4%	1.47
Pediatrics	0.0%	67.0%	N/A	66.9%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	26.9%	61.6%	0.44	61.8%	0.44	35.7%	0.76	24.6%	1.10
Average Census (Patients)									
Adult Medical-Surgical	4.9	24.9	0.20	26.8	0.18	5.6	0.87	4.5	1.08
Obstetrics	1.2	5.0	0.24	4.5	0.27	8.0	1.46	0.8	1.47
Pediatrics	0.0	1.7	N/A	2.8	N/A	0.0	N/A	0.0	N/A
Total Hospital	6.7	44.9	0.15	55.6	0.12	8.1	0.84	5.4	1.24
Average Length of Stay (Days)									
Adult Medical-Surgical	3.2	4.5	0.70	4.5	0.70	3.8	0.84	2.2	1.46
Obstetrics	2.3	2.4	0.95	2.6	0.89	2.1	1.10	2.2	1.05
Pediatrics	0.0	3.8	N/A	4.6	N/A	0.0	N/A	0.0	N/A
Total Hospital	3.0	4.9	0.61	5.1	0.59	3.8	0.78	2.6	1.14
Surgical Operations									
Inpatient	174	989	0.18	948	0.18	135	1.29	146	1.19
Outpatient	1,600	4,208	0.38	4,423	0.36	1,616	0.99	1,226	1.31
Inpatient as % of All Surgeries	9.8%	19.0%	0.52	17.6%	0.56	7.7%	1.28	10.6%	0.92
Outpatient Visits									
Non-Emergency Visits	46,790	131,799	0.36	185,542	0.25	55,406	0.84	59,410	0.79
Emergency Visits	13,179	16,822	0.78	18,373	0.72	8,784	1.50	11,396	1.16
Full-Time Equivalents (FTEs)									
Administrators	1.1	17.5	0.06	18.2	0.06	10.8	0.10	0.8	1.35
Nurses, Licensed	85.3	232.9	0.37	281.6	0.30	65.3	1.31	96.4	0.88
Ancillary Nursing Personnel	0.0	42.6	N/A	39.5	N/A	8.4	N/A	0.0	N/A
All Other Personnel	114.1	453.0	0.25	649.6	0.18	151.7	0.75	122.2	0.93
Total FTEs	200.5	746.0	0.27	989.0	0.20	236.3	0.85	219.4	0.91
FTEs per 100 Patient Census (Adjusted)									
Administrators	2.4	12.3	0.20	11.4	0.21	21.5	0.11	1.6	1.52
Nurses, Licensed	187.3	163.8	1.14	176.3	1.06	129.7	1.44	188.5	0.99
Ancillary Nursing Personnel	0.0	30.0	N/A	24.8	N/A	16.8	N/A	0.0	N/A
All Other Personnel	250.8	318.6	0.79	406.7	0.62	301.4	0.83	239.0	1.05
Total FTEs	440.5	524.6	0.84	619.1	0.71	469.3	0.94	429.2	1.03
Total Hospital:	Contract with:		Medi	care-certified Sv	Newborn Nursery:				

Beds Set Up & Staffed 25
Discharges 827
Inpatient Days 2,457

ntract with:
Health Maintenance
Organization (HMO)
Preferred Provider
Organization (PPO)

Yes

Yes

Medicare-certified Swing Be Average Beds Used Discharges Inpatient Days Newborn Nursery:0Bassinets40Total Births1350Newborn Days145

# 143 SSM Health Waupun Memorial Hospital

Waupun, WI 53963

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	17	559	1,779	28.7%	4.9	3.2
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	1	4	77	240	0.0%	0.7	3.1
Pediatric, acute	3	0	0	0	0.0%	0.0	0.0
Obstetrics	1	4	191	438	30.0%	1.2	2.3
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	1	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0
Burn Care	3	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	3	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	0	2	1.1	Surgical Personnel	1	5	3.9
Physicians & Dentists	4	2	4.8	Radiological Services Personnel	9	9	15.0
Medical & Dental Residents	0	0	0.0	Respiratory Therapists	1	2	2.5
Dental Hygienists	0	0	0.0	Occupational Therapists	0	2	1.3
Registered Nurses	27	82	79.4	Occupational Therapy Assistants/Aides	0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists	5	0	5.0
Licensed Practical Nurses	0	1	0.4	Physical Therapy Assistants/Aides	0	1	0.2
Ancillary Nursing Personnel	0	0	0.0	Recreational Therapists	0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists	1	1	1.4
Nurse Practitioners	2	0	2.0	Psychologists	1	2	2.6
Certified Registered Nurse Anesthetists	3	1	3.5	Social Workers	0	2	1.6
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals	10	36	31.9
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel	21	38	37.6
Pharmacy Personnel	3	1	3.9				
Clinical Laboratory Personnel	0	0	0.0	1	otal 88	191	200.5

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 143 SSM Health Waupun Memorial Hospital

Waupun, WI 53963			All GMS Ho	spitals	Analysis Are	ea	Volume G	roup	FY 2023 vs. 2022	
Selected Financial Statistics		FY 2023	Value	Ratio	1 Value	Ratio	3 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$77,581,679	47.0%	48.2%	0.98	43.0%	1.09	50.4%	0.93	48.5%	0.97
Medical Assistance	\$17,296,695	10.5%	14.2%	0.74	12.2%	0.86	11.9%	0.88	10.3%	1.02
Commercial	\$66,612,801	40.4%	32.4%	1.25	35.7%	1.13	34.9%	1.16	39.0%	1.04
All Other	\$3,520,324	2.1%	5.2%	0.41	9.2%	0.23	2.7%	0.78	2.2%	0.96
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$57,769,135	35.0%	37.1%	0.94	33.3%	1.05	34.8%	1.01	33.4%	1.05
Medical Assistance	\$12,452,208	7.5%	11.2%	0.67	9.7%	0.78	8.4%	0.90	7.2%	1.06
Commercial	\$31,766,331	19.3%	14.9%	1.29	17.9%	1.08	13.4%	1.44	17.4%	1.11
Charity Care	\$2,245,738	1.4%	0.7%	1.86	0.6%	2.19	0.7%	1.97	0.4%	3.66
Bad Debt	-\$1,549,781	-0.9%	0.8%	N/A	0.9%	N/A	1.0%	N/A	1.9%	N/A
All Other	\$2,978,601	1.8%	3.1%	0.58	5.1%	0.35	1.9%	0.97	0.8%	2.34
Total Deductions	\$105,662,232	64.0%	67.9%	0.94	67.5%	0.95	60.1%	1.07	61.0%	1.05
Other Revenue & Net Gains of										
Other Revenue as % of Tota		1.1%	6.4%	0.17	3.6%	0.30	3.7%	0.29	0.9%	1.20
Net Gains/Losses as % of N	let Income	0.0%	11.1%	N/A	53.3%	N/A	21.8%	N/A	0.0%	N/A
Expenses as % of Total Expe										
Salary/Fringe Benefits	\$24,224,985	49.0%	41.6%	1.18	45.0%	1.09	46.1%	1.06	47.3%	1.04
Supplies & Services	\$22,080,659	44.7%	52.7%	0.85	48.7%	0.92	46.6%	0.96	45.2%	0.99
Capital Component	\$3,101,960	6.3%	5.7%	1.09	6.4%	0.98	7.3%	0.86	7.5%	0.84
Fiscal Statistics										
Operating Margin (%)		17.6%	6.4%	2.77	3.7%	4.72	8.5%	2.06	15.2%	1.16
Total Hospital Net Income (9	%)	17.6%	7.1%	2.48	7.7%	2.30	10.7%	1.65	15.2%	1.16
Return on Equity (%)	,,,,	11.4%	3.1%	3.72	3.8%	2.98	2.9%	3.95	10.2%	1.12
Current Ratio		131.8	2.9	45.87	3.0	43.43	1.7	76.56	20.3	6.50
Days in Net Patient Account	s Receivable	40.3	85.9	0.47	65.9	0.61	136.5	0.29	32.0	1.26
Average Payment Period		3.5	125.5	0.03	98.2	0.04	286.0	0.01	20.6	0.17
Equity Financing (%)		99.5%	57.8%	1.72	50.5%	1.97	49.5%	2.01	97.0%	1.03
Long-Term Debt to Equity R	atio	0.0	0.4	N/A	0.4	N/A	0.6	N/A	0.0	N/A
Times Interest Earned	dio	0.0	12.0	N/A	9.1	N/A	15.7	N/A	0.0	N/A
Total Asset Turnover		0.6	0.4	1.51	0.5	1.35	0.3	2.44	0.7	0.96
Average Age of Plant (Years	:)	6.7	19.6	0.34	15.8	0.42	26.1	0.26	4.8	1.38
Increase (Decrease) Total N		5.5%	3.9%	1.39	7.9%	0.69	9.7%	0.57	1.4%	4.01
Outpatient Gross Revenue (		86.1%	67.6%	1.27	64.7%	1.33	84.3%	1.02	86.3%	1.00
Net Revenue Statistics	(70 01 10141 01 11)			J; <del>4</del> 1		1.00.		1.02		1.00.
Inpatient Net Revenue per I	Discharge	\$13,134	\$19,469	0.67	\$21,761	0.60	\$14,823	0.89	\$12,172	1.08
Inpatient Net Revenue per D		\$4,696	\$3,859	1.22	\$4,214	1.11	\$3,524	1.33	\$3,557	1.32
Outpatient Net Revenue per		\$783	\$875	0.89	\$819	0.96	\$832	0.94	\$702	1.12
		;			φοισ	;				1.12
Income Stat		C		ssets	<b>#255,005</b>			ities & Fun	d Balances	<b>Ф450 470</b>
Gross Patient Revenue (GPR)	\$165,011,498		sh Equivalents		\$355,905		nt Liabilities			\$452,472
Less Deductions	\$105,662,232		Receivables		\$6,548,639 \$517,104		Term Debt			\$0 \$11.276
Net Patient Revenue	\$59,349,266	Other Rece	eivables		\$517,104		Liabilities			-\$11,276
Plus Other Revenue	\$642,114	i land Della	ingo 0 Fi	at (NIat)	<b>#33 003 07</b> 5	Sub	total			\$441,196
Total Revenue	\$59,991,378		ings & Equipmer	it (Net)	\$33,063,375	i Hans	stricted Coad De	lanca	<b>ው</b>	0 600 407
Less Expenses	\$49,407,604	Other Asse	เร		\$52,579,300		stricted Fund Ba			2,623,127
Non-Operating Gains/Losses	\$0	Total Asset	_		<b>#00.004.000</b>		icted Fund Bala			\$375,013
Net Income	\$10,583,774	Total Asset	S		\$93,064,323	iotal	Liabilities & Fun	ia Balance	\$93	3,064,323

# 145 Aspirus Wausau Hospital

333 Pine Ridge Boulevard Wausau, WI 54401

715-847-2121

Discharges

Inpatient Days

13,142

36,904

Fiscal Year:

Control:

Type: GMS

General Medical & Surgical

07/01 to 06/30

Other Not-For-Profit

County: Analysis Area: Volume Group:

0

0

**Total Births** 

Newborn Days

1,326

5,411

Marathon North Central (6)

		All GMS Hospitals		Analysis	Area	Volume Group		FY 2023 vs	s. 2022
				6		7			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	30.0%	61.5%	0.49	56.9%	0.53	75.8%	0.40	45.2%	0.66
Obstetrics	36.3%	41.1%	0.88	33.7%	0.25	51.5%	0.70	46.3%	0.78
Pediatrics	62.9%	67.0%	0.94	64.1%	0.98	55.6%	1.13	97.1%	0.65
Total Hospital	32.5%	61.6%	0.53	51.1%	0.64	70.4%	0.46	66.9%	0.49
Average Census (Patients)									
Adult Medical-Surgical	12.6	24.9	0.50	14.9	0.85	100.5	0.13	19.9	0.63
Obstetrics	8.3	5.0	1.67	3.0	2.75	13.4	0.62	9.7	0.86
Pediatrics	26.4	1.7	15.40	2.6	10.29	4.8	15.40	34.9	0.76
Total Hospital	101.1	44.9	2.25	28.6	3.53	190.9	0.53	204.8	0.49
Average Length of Stay (Days)									
Adult Medical-Surgical	3.4	4.5	0.74	4.7	0.73	4.8	0.70	5.4	0.63
Obstetrics	2.2	2.4	0.91	2.4	0.93	2.5	0.88	1.3	1.69
Pediatrics	4.7	3.8	1.25	4.1	1.14	4.2	1.14	6.9	0.68
Total Hospital	2.8	4.9	0.58	4.1	0.68	5.2	0.54	5.4	0.52
Surgical Operations									
Inpatient	7,524	989	7.61	1,050	7.16	3,644	2.07	7,171	1.05
Outpatient	12,181	4,208	2.89	4,075	2.99	11,922	1.02	12,232	1.00
Inpatient as % of All Surgeries	38.2%	19.0%	2.01	20.5%	1.86	23.4%	1.63	37.0%	1.03
Outpatient Visits									
Non-Emergency Visits	191,356	131,799	1.45	89,194	2.15	419,931	0.46	205,682	0.93
Emergency Visits	35,122	16,822	2.09	12,167	2.89	42,605	0.82	35,888	0.98
Full-Time Equivalents (FTEs)									
Administrators	187.8	17.5	10.74	21.2	8.84	59.1	3.18	110.9	1.69
Nurses, Licensed	1,487.8	232.9	6.39	219.5	6.78	886.0	1.68	648.1	2.30
Ancillary Nursing Personnel	793.1	42.6	18.61	62.9	12.61	175.9	4.51	219.7	3.61
All Other Personnel	2,520.9	453.0	5.56	424.5	5.94	1,728.4	1.46	1,007.3	2.50
Total FTEs	4,989.5	746.0	6.69	728.1	6.85	2,849.5	1.75	1,986.0	2.51
FTEs per 100 Patient Census (Adjusted)									
Administrators	37.4	12.3	3.04	16.3	2.29	11.2	3.34	21.3	1.75
Nurses, Licensed	296.0	163.8	1.81	168.3	1.76	167.8	1.76	124.6	2.37
Ancillary Nursing Personnel	157.8	30.0	5.26	48.2	3.27	33.3	4.73	42.3	3.73
All Other Personnel	501.5	318.6	1.57	325.5	1.54	327.4	1.53	193.7	2.59
Total FTEs	992.6	524.6	1.89	558.3	1.78	539.8	1.84	381.9	2.60
Total Hospital:	Contract with:		Medicare-certified Swing Beds:				Newborn	Nursery:	
Beds Set Up & Staffed 311	Health Maintenance			Average Beds Us		0	Bassi	•	23
D: 1 ' 40.440		Yes	_	~		•		5	000

Yes

Yes

Organization (HMO)

Organization (PPO)

Preferred Provider

Discharges

Inpatient Days

# **145 Aspirus Wausau Hospital** Wausau, WI 54401

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	42	1,359	4,593	30.0%	12.6	3.4
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	1	12	24	331	7.6%	0.9	13.8
Hospice	1	10	540	4,898	134.2%	13.4	9.1
Acute Long-Term Care	3	0	0	0	0.0%	0.0	0.0
Other Acute	1	136	3,347	10,543	0.0%	28.9	3.1
Pediatric, acute	1	42	2,037	9,635	62.9%	26.4	4.7
Obstetrics	1	23	1,378	3,045	36.3%	8.3	2.2
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	4	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	1	16	253	660	11.3%	1.8	2.6
Cardiac Intensive Unit	1	12	299	789	18.0%	2.2	2.6
Pediatric Intensive Care	4	0	0	0	0.0%	0.0	0.0
Burn Care	4	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	4	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	1	18	337	2,410	36.7%	6.6	7.2
Other Intensive Care	4	0	0	0	0.0%	0.0	0.0
Subacute care	4	0	0	0	0.0%	0.0	0.0
Other inpatient	4	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	184	3	187.8	Surgical Personnel	57	80	157.0
Physicians & Dentists	0	0	0.0	Radiological Services Personnel	118	93	234.3
Medical & Dental Residents	20	0	20.0	Respiratory Therapists	4	3	7.8
Dental Hygienists	0	0	0.0	Occupational Therapists	25	15	42.3
Registered Nurses	750	519	1,398.8	Occupational Therapy Assistants/Aides	2	0	2.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists	25	21	45.3
Licensed Practical Nurses	21	63	89.0	Physical Therapy Assistants/Aides	12	15	26.8
Ancillary Nursing Personnel	283	628	793.1	Recreational Therapists	4	3	7.8
Physician Assistants	0	0	0.0	Dietitians & Nutritionists	4	10	15.8
Nurse Practitioners	0	0	0.0	Psychologists	0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers	0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals	180	259	495.7
Health Info Mgmt-Administrators/Technicians	12	5	18.3	All Other Personnel	615	598	1,096.9
Pharmacy Personnel	109	47	164.2				
Clinical Laboratory Personnel	68	33	113.5		Total 2,514	2,437	4,989.5

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

# 145 Aspirus Wausau Hospital

Wausau, WI 54401			All GMS Hos	spitals	Analysis Are	ea	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	6 Value	Ratio	7 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$992,635,519	52.1%	48.2%	1.08	51.9%	1.00	48.7%	1.07	50.2%	1.04
Medical Assistance	\$232,407,859	12.2%	14.2%	0.86	13.6%	0.90	13.0%	0.94	12.2%	1.00
Commercial	\$551,259,398	28.9%	32.4%	0.89	28.8%	1.00	32.4%	0.89	30.8%	0.94
All Other	\$129,799,168	6.8%	5.2%	1.30	5.7%	1.19	5.9%	1.15	6.8%	1.00
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$759,063,756	39.8%	37.1%	1.07	38.3%	1.04	38.0%	1.05	38.3%	1.04
Medical Assistance	\$202,591,195	10.6%	11.2%	0.95	10.8%	0.99	10.4%	1.02	10.3%	1.03
Commercial	\$206,778,025	10.8%	14.9%	0.73	10.2%	1.07	15.8%	0.69	11.1%	0.98
Charity Care	\$9,338,004	0.5%	0.7%	0.67	0.5%	1.02	0.8%	0.61	0.6%	0.82
Bad Debt	\$6,526,305	0.3%	0.8%	0.40	0.7%	0.51	0.8%	0.44	0.2%	1.63
All Other	\$76,042,550	4.0%	3.1%	1.27	3.7%	1.07	3.4%	1.18	3.5%	1.15
Total Deductions	\$1,260,339,835	66.1%	67.9%	0.97	64.1%	1.03	69.2%	0.96	63.9%	1.03
Other Revenue & Net Gains of	•									
Other Revenue as % of Tota		4.0%	6.4%	0.62	3.3%	1.21	7.4%	0.54	5.3%	0.75
Net Gains/Losses as % of N	let Income	8.8%	11.1%	0.80	43.0%	0.20	7.6%	1.17	N/A	N/A
Expenses as % of Total Expe	nses									
Salary/Fringe Benefits	\$209,761,157	33.4%	41.6%	0.80	38.8%	0.86	40.0%	0.84	35.9%	0.93
Supplies & Services	\$382,776,751	61.0%	52.7%	1.16	56.2%	1.08	54.9%	1.11	58.9%	1.04
Capital Component	\$34,840,242	5.6%	5.7%	0.97	4.9%	1.13	5.1%	1.09	5.2%	1.07
Fiscal Statistics	•									
Operating Margin (%)		6.7%	6.4%	1.05	1.4%	4.69	5.8%	1.15	7.9%	0.85
Total Hospital Net Income (	%)	7.3%	7.1%	1.03	2.5%	2.94	6.3%	1.17	3.9%	1.89
Return on Equity (%)	,	12.0%	3.1%	3.92	0.6%	21.62	4.7%	2.58	4.0%	2.96
Current Ratio		3.0	2.9	1.05	1.0	2.90	5.7	0.53	3.0	1.00
Days in Net Patient Account	ts Receivable	63.8	85.9	0.74	174.2	0.37	57.7	1.11	62.8	1.02
Average Payment Period		27.9	125.5	0.22	378.0	0.07	46.2	0.60	37.2	0.75
Equity Financing (%)		48.3%	57.8%	0.84	34.7%	1.39	72.7%	0.66	63.2%	0.76
Long-Term Debt to Equity R	atio	8.0	0.4	1.96	1.1	0.68	0.2	3.90	0.4	1.93
Times Interest Earned		11.3	12.0	0.94	5.7	1.99	12.2	0.93	7.7	1.46
Total Asset Turnover		1.6	0.4	3.82	0.2	7.38	0.7	2.21	1.1	1.49
Average Age of Plant (Years	s)	12.1	19.6	0.62	39.8	0.30	13.4	0.90	11.6	1.04
Increase (Decrease) Total N	let Patient Revenue	0.0%	3.9%	0.01	3.0%	0.01	3.5%	0.01	6.5%	0.01
Outpatient Gross Revenue	(% of Total GPR)	59.6%	67.6%	0.88	73.4%	0.81	62.1%	0.96	59.2%	1.01
Net Revenue Statistics										
Inpatient Net Revenue per I	Discharge	\$18,462	\$19,469	0.95	\$16,243	1.14	\$22,156	0.83	\$19,004	0.97
Inpatient Net Revenue per I	Day	\$3,271	\$3,859	0.85	\$3,215	1.02	\$4,083	0.80	\$3,386	0.97
Outpatient Net Revenue per	r Visit	\$1,809	\$875	2.07	\$1,234	1.47	\$987	1.83	\$1,603	1.13
Income Stat	ement		As	sets		: .	Liabili	ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$1,906,101,945	Cash & Ca	sh Equivalents		\$3,452,752	Curre	nt Liabilities		\$46	3,036,661
Less Deductions	\$1,260,339,835		t Receivables		\$112,857,025		Term Debt			2,994,323
Net Patient Revenue	\$645,762,110	Other Rece			\$0		Liabilities			1,090,521
Plus Other Revenue	\$26,693,282	:			, -		total			3,121,505
Total Revenue	\$672,455,391	Land, Build	dings & Equipmen	nt (Net)	\$262,203,716					
Less Expenses	\$627,378,150	Other Asse		` '	\$33,681,606		stricted Fund Ba	lance	\$199	9,073,595
Non-Operating Gains/Losses	\$4,355,215						icted Fund Bala			\$0
Net Income	\$49,432,456	Total Asset	S		\$412,195,099	Total	Liabilities & Fun	d Balance	\$412	2,195,100
					, , , , , , , , , , , , , , , , , , , ,					

#### 150 Aurora West Allis Medical Center

8901 W Lincoln Avenue West Allis, WI 53227 414-328-6000 Fiscal Year: Type:

Control:

01/01 to 12/31 GMS County: Analysis Area: Milwaukee Milwaukee County (2B)

General Medical & Surgical

Other Not-For-Profit

Volume Group:

		All GMS Ho	spitals	Analysis . 2B	Area	Volume G 7	roup	FY 2023 vs.	2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	44.8%	61.5%	0.73	76.0%	0.59	75.8%	0.59	57.2%	0.78
Obstetrics	46.6%	41.1%	1.13	50.2%	0.51	51.5%	0.90	51.2%	0.91
Pediatrics	0.0%	67.0%	N/A	92.5%	N/A	55.6%	N/A	0.0%	N/A
Total Hospital	49.0%	61.6%	0.80	76.0%	0.64	70.4%	0.70	57.4%	0.85
Average Census (Patients)							971 9		
Adult Medical-Surgical	40.8	24.9	1.64	84.6	0.48	100.5	0.41	52.0	0.78
Obstetrics	25.6	5.0	5.12	19.6	1.31	13.4	1.92	28.2	0.91
Pediatrics	0.0	1.7	N/A	9.0	N/A	4.8	N/A	0.0	N/A
Total Hospital	107.8	44.9	2.40	130.7	0.83	190.9	0.56	126.3	0.85
Average Length of Stay (Days)									
Adult Medical-Surgical	4.4	4.5	0.96	5.4	0.81	4.8	0.91	4.5	0.98
Obstetrics	2.6	2.4	1.07	2.6	1.00	2.5	1.04	2.8	0.94
Pediatrics	0.0	3.8	N/A	3.4	N/A	4.2	N/A	0.0	N/A
Total Hospital	4.5	4.9	0.92	6.0	0.74	5.2	0.86	5.3	0.85
Surgical Operations									
Inpatient	2,102	989	2.13	2,630	0.80	3,644	0.58	2,721	0.77
Outpatient	6,461	4,208	1.54	5,126	1.26	11,922	0.54	4,682	1.38
Inpatient as % of All Surgeries	24.5%	19.0%	1.29	33.9%	0.72	23.4%	1.05	36.8%	0.67
Outpatient Visits									
Non-Emergency Visits	130,389	131,799	0.99	218,170	0.60	419,931	0.31	111,833	1.17
Emergency Visits	39,532	16,822	2.35	34,394	1.15	42,605	0.93	38,720	1.02
Full-Time Equivalents (FTEs)									
Administrators	25.0	17.5	1.43	42.7	0.59	59.1	0.42	26.0	0.96
Nurses, Licensed	517.6	232.9	2.22	550.7	0.94	886.0	0.58	472.6	1.10
Ancillary Nursing Personnel	135.2	42.6	3.17	120.2	1.13	175.9	0.77	137.2	0.99
All Other Personnel	1,349.8	453.0	2.98	947.6	1.42	1,728.4	0.78	1,382.5	0.98
Total FTEs	2,027.5	746.0	2.72	1,661.2	1.22	2,849.5	0.71	2,018.3	1.00
FTEs per 100 Patient Census (Adjusted)									
Administrators	9.5	12.3	0.77	14.4	0.66	11.2	0.85	9.4	1.01
Nurses, Licensed	196.8	163.8	1.20	185.1	1.06	167.8	1.17	170.6	1.15
Ancillary Nursing Personnel	51.4	30.0	1.71	40.4	1.27	33.3	1.54	49.5	1.04
All Other Personnel	513.1	318.6	1.61	318.5	1.61	327.4	1.57	498.9	1.03
Total FTEs	770.7	524.6	1.47	558.3	1.38	539.8	1.43	728.4	1.06
Total Hospital: (	Contract with:	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1					Nurserv:		

Yes

Yes

Total Hospital:Beds Set Up & Staffed220Discharges8,818Inpatient Days39,365

Contract with:

Health Maintenance
Organization (HMO)

Preferred Provider
Organization (PPO)

Medicare-certified Swing Beds: Average Beds Used Discharges Inpatient Days Newborn Nursery:

0 Bassinets 37

0 Total Births 3,372

0 Newborn Days 5,904

# 150 Aurora West Allis Medical Center

West Allis, WI 53227

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	91	3,395	14,884	44.8%	40.8	4.4
Orthopedic	1	35	1,253	6,050	47.4%	16.6	4.8
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	4	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	55	3,606	9,358	46.6%	25.6	2.6
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	1	16	377	2,770	47.4%	7.6	7.3
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	3	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	3	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	1	23	331	6,303	75.1%	17.3	19.0
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	4	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	25	0	25.0	Surgical Personnel		45	17	53.9
Physicians & Dentists	102	22	111.4	Radiological Services Personnel		57	32	75.5
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		13	2	13.0
Dental Hygienists	0	0	0.0	Occupational Therapists		9	13	15.7
Registered Nurses	364	167	446.1	Occupational Therapy Assistants/Aides		1	0	1.0
Certified Nurse Midwives	7	2	7.6	Physical Therapists		18	16	25.2
Licensed Practical Nurses	11	5	13.6	Physical Therapy Assistants/Aides		7	14	9.9
Ancillary Nursing Personnel	89	121	135.2	Recreational Therapists		0	2	0.6
Physician Assistants	9	2	10.5	Dietitians & Nutritionists		4	3	5.8
Nurse Practitioners	24	6	27.8	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	8	2	8.7	Social Workers		6	9	10.8
Clinical Nurse Specialists	10	5	13.8	All Other Health Professionals		104	47	119.4
Health Info Mgmt-Administrators/Technicians	18	2	19.4	All Other Personnel		372	127	427.7
Pharmacy Personnel	36	18	42.6					
Clinical Laboratory Personnel	280	108	332.4		Total	1,681	765	2,027.5

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 150 Aurora West Allis Medical Center

West Allis, WI 53227			All GMS Ho	spitals	Analysis Are	а	Volume G	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	2B Value	Ratio	7 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$525,579,159	43.3%	48.2%	0.90	47.5%	0.91	48.7%	0.89	43.2%	1.00
Medical Assistance	\$232,828,499	19.2%	14.2%	1.35	20.6%	0.93	13.0%	1.48	19.0%	1.01
Commercial	\$416,476,585	34.3%	32.4%	1.06	29.1%	1.18	32.4%	1.06	34.8%	0.99
All Other	\$39,349,371	3.2%	5.2%	0.62	2.7%	1.18	5.9%	0.55	3.1%	1.04
Deductions as % of Total Gros	ss Patient Revenue									
Medicare	\$445,413,669	36.7%	37.1%	0.99	38.0%	0.97	38.0%	0.97	36.7%	1.00
Medical Assistance	\$189,669,179	15.6%	11.2%	1.40	16.0%	0.98	10.4%	1.50	15.3%	1.02
Commercial	\$218,301,993	18.0%	14.9%	1.21	14.2%	1.26	15.8%	1.14	17.9%	1.00
Charity Care	\$14,395,833	1.2%	0.7%	1.62	1.0%	1.25	0.8%	1.47	1.0%	1.19
Bad Debt	\$10,821,921	0.9%	0.8%	1.05	0.8%	1.17	0.8%	1.15	0.8%	1.08
All Other	\$16,035,026	1.3%	3.1%	0.42	1.4%	0.93	3.4%	0.39	1.6%	0.85
Total Deductions	\$894,637,621	73.7%	67.9%	1.09	71.4%	1.03	69.2%	1.06	73.3%	1.01
Other Revenue & Net Gains of										
Other Revenue as % of Tota		3.0%	6.4%	0.47	9.2%	0.33	7.4%	0.41	2.4%	1.24
Net Gains/Losses as % of N		0.2%	11.1%	0.02	N/A	N/A	7.6%	0.03	0.1%	3.28
Expenses as % of Total Exper										
Salary/Fringe Benefits	\$107,773,463	41.8%	41.6%	1.01	33.3%	1.26	40.0%	1.04	42.1%	0.99
Supplies & Services	\$136,635,159	53.0%	52.7%	1.01	61.4%	0.86	54.9%	0.97	52.8%	1.00
Capital Component	\$13,387,223	5.2%	5.7%	0.90	5.3%	0.99	5.1%	1.02	5.1%	1.02
Fiscal Statistics		<del></del>								!!!
Operating Margin (%)		21.8%	6.4%	3.42	9.2%	2.37	5.8%	3.74	14.3%	1.52
Total Hospital Net Income (%	<b>6</b> )	21.8%	7.1%	3.07	5.8%	3.77	6.3%	3.48	14.3%	1.53
Return on Equity (%)	٠,	6.0%	3.1%	1.98	4.0%	1.50	4.7%	1.30	3.8%	1.61
Current Ratio		58.1	2.9	20.24	13.4	4.33	5.7	10.23	53.7	1.08
Days in Net Patient Accounts	s Receivable	59.5	85.9	0.69	55.9	1.07	57.7	1.03	54.5	1.09
Average Payment Period	3 1 (OCCIVADIO	28.0	125.5	0.22	25.4	1.10	46.2	0.61	28.9	0.97
Equity Financing (%)		98.4%	57.8%	1.70	88.1%	1.12	72.7%	1.35	95.6%	1.03
Long-Term Debt to Equity Ra	atio	0.0	0.4	N/A	0.1	N/A	0.2	N/A	0.0	N/A
Times Interest Earned	3110	37.4	12.0	3.11	9.8	3.83	12.2	3.05	22.9	1.64
Total Asset Turnover		0.3	0.4	0.65	0.7	0.38	0.7	0.38	0.3	1.05
Average Age of Plant (Years	\	17.3	19.6	0.88	13.4	1.28	13.4	1.29	16.9	1.02
Increase (Decrease) Total N		8.3%	3.9%	2.11	2.3%	3.61	3.5%	2.40	-1.4%	N/A
Outpatient Gross Revenue (		63.6%	67.6%	0.94	56.1%	1.13	62.1%	1.02	60.4%	1.05
Net Revenue Statistics	70 OF TOTAL OF TY	09.070	07.070	0.94				1.02	00.470	1.05.
Inpatient Net Revenue per D	lischarge	\$16,105	\$19,469	0.83	\$27,430	0.59	\$22,156	0.73	\$15,644	1.03
Inpatient Net Revenue per D		\$4,065	\$3,859	1.05	\$4,579	0.89	\$4,083	1.00	\$3,428	1.03
Outpatient Net Revenue per			\$875	1.27	\$907	1.22	\$987			1.19
		\$1,109	1		φ907	1.22	1	1.12	\$1,108	1.00
Income State				sets	<b>M4 044 405 040</b>			ties & Fun	d Balances	050 057
Gross Patient Revenue (GPR)	\$1,214,233,612		sh Equivalents		\$1,041,135,940		ent Liabilities		\$18	3,952,257
Less Deductions	\$894,637,621		Receivables		\$52,116,375	, .	-Term Debt			\$0
Net Patient Revenue	\$319,595,991	Other Rece	eivables		\$512,646		Liabilities			\$665,545
Plus Other Revenue	\$9,920,409			1 (N L 1)	#00 000 000	Sub	ototal		\$19	9,617,802
Total Revenue	\$329,516,402		lings & Equipmer	nt (Net)	\$86,393,996		<del> </del>		<b>.</b>	
Less Expenses	\$257,795,845	Other Asse	ets		\$9,130,123		stricted Fund Ba		\$1,169	9,671,278
Non-Operating Gains/Losses	\$147,683	i					icted Fund Bala			\$0
Net Income	\$71,868,240	Total Asset	S		\$1,189,289,080	otal	Liabilities & Fun	d Balance	\$1,189	9,289,080

# 151 Froedtert West Bend Hospital

3200 Pleasant Valley Road West Bend, WI 53095 262-334-5533

Fiscal Year: Type:

07/01 to 06/30 GMS

County: Analysis Area: General Medical & Surgical

Washington Southeastern (2A)

Volume Group:

Control: Other Not-For-Profit

		All GMS Ho	ospitals	Analysis 2A	Area	Volume G 5	roup	FY 2023 v	s. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	64.2%	61.5%	1.05	63.8%	1.01	54.8%	1.17	72.3%	0.89
Obstetrics	38.2%	41.1%	0.93	44.7%	0.10	34.5%	1.10	30.0%	1.27
Pediatrics	0.0%	67.0%	N/A	0.0%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	61.0%	61.6%	0.99	63.4%	0.96	59.6%	1.02	64.6%	0.94
Average Census (Patients)									
Adult Medical-Surgical	21.8	24.9	0.88	22.9	0.95	15.8	1.38	24.6	0.89
Obstetrics	4.6	5.0	0.91	5.1	0.90	2.9	1.56	3.6	1.27
Pediatrics	0.0	1.7	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	42.7	44.9	0.95	42.7	1.00	29.6	1.44	45.2	0.94
Average Length of Stay (Days)									
Adult Medical-Surgical	4.1	4.5	0.89	4.3	0.94	4.2	0.98	3.7	1.09
Obstetrics	2.2	2.4	0.90	2.3	0.94	2.3	0.94	2.1	1.02
Pediatrics	0.0	3.8	N/A	0.0	N/A	0.0	N/A	0.0	N/A
Total Hospital	3.9	4.9	0.80	4.5	0.86	4.4	0.88	3.9	0.99
Surgical Operations									
Inpatient	574	989	0.58	1,038	0.55	409	1.40	742	0.77
Outpatient	2,860	4,208	0.68	4,019	0.71	2,735	1.05	2,502	1.14
Inpatient as % of All Surgeries	16.7%	19.0%	0.88	20.5%	0.81	13.0%	1.28	22.9%	0.73
Outpatient Visits									
Non-Emergency Visits	79,508	131,799	0.60	117,094	0.68	92,528	0.86	70,563	1.13
Emergency Visits	17,171	16,822	1.02	18,746	0.92	17,976	0.96	15,910	1.08
Full-Time Equivalents (FTEs)									
Administrators	29.7	17.5	1.70	14.2	2.10	12.7	2.34	30.1	0.99
Nurses, Licensed	157.0	232.9	0.67	188.0	0.84	137.2	1.14	150.6	1.04
Ancillary Nursing Personnel	21.1	42.6	0.49	37.4	0.56	29.9	0.71	21.6	0.98
All Other Personnel	279.0	453.0	0.62	333.2	0.84	239.1	1.17	284.2	0.98
Total FTEs	486.8	746.0	0.65	572.8	0.85	418.9	1.16	486.4	1.00
FTEs per 100 Patient Census (Adjusted)									
Administrators	24.5	12.3	1.99	10.1	2.42	10.9	2.25	27.0	0.91
Nurses, Licensed	129.6	163.8	0.79	134.3	0.97	117.7	1.10	135.2	0.96
Ancillary Nursing Personnel	17.4	30.0	0.58	26.7	0.65	25.6	0.68	19.3	0.90
All Other Personnel	230.3	318.6	0.72	238.0	0.97	205.0	1.12	255.0	0.90
Total FTEs	401.9	524.6	0.77	409.2	0.98	359.2	1.12	436.5	0.92
Total Hospital:	Contract with:		Medi	care-certified S	wing Beds:		Newborn	Nurserv:	
Beds Set Up & Staffed 70	Health Maintenance	e Vaa		verage Beds Us		0	Bassir	•	21

Beds Set Up & Discharges 4,039 Inpatient Days 15,592

Organization (HMO) Preferred Provider Organization (PPO)

Yes Yes Discharges Inpatient Days 0 Total Births 740 0 Newborn Days 1,466

# 151 Froedtert West Bend Hospital

West Bend, WI 53095

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	34	1,967	7,973	64.2%	21.8	4.1
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	3	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	2	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	12	766	1,671	38.2%	4.6	2.2
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	6	197	1,285	58.7%	3.5	6.5
Step-Down (Special Care)	1	18	1,109	4,663	71.0%	12.8	4.2
Neonatal Intensive/Intermediate Care	2	0	0	0	0.0%	0.0	0.0
Other Intensive Care	3	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	3	0	0_	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		N	lumber	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	F	ull-Time	Part-Time	FTE
Administrators/Assistant Administrators	28	3	29.7	Surgical Personnel		9	4	11.2
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		22	29	41.1
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		6	8	8.9
Dental Hygienists	0	0	0.0	Occupational Therapists		1	2	2.7
Registered Nurses	83	120	155.0	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		1	2	2.2
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		1	0	1.0
Ancillary Nursing Personnel	8	31	21.1	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		2	2	2.9
Nurse Practitioners	1	0	1.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		3	2	3.9
Clinical Nurse Specialists	1	0	1.0	All Other Health Professionals		39	52	69.7
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		53	54	84.9
Pharmacy Personnel	18	11	21.4					
Clinical Laboratory Personnel	17	8	21.5		Total	296	334	486.8

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 151 Froedtert West Bend Hospital

West Bend, WI 53095			All GMS Ho	spitals	Analysis Are	a	Volume G	roup	FY 2023 v	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	2A Value	Ratio	5 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue				2 -11 -1 -		2 2.0 2.2			
Medicare	\$264,653,493	56.1%	48.2%	1.16	53.0%	1.06	51.3%	1.09	53.1%	1.06
Medical Assistance	\$43,729,471	9.3%	14.2%	0.65	11.4%	0.82	15.3%	0.61	9.0%	1.03
Commercial	\$152,646,456	32.4%	32.4%	1.00	32.8%	0.99	29.5%	1.10	35.4%	0.92
All Other	\$10,534,948	2.2%	5.2%	0.43	2.8%	0.80	3.8%	0.59	2.6%	0.8
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$218,756,419	46.4%	37.1%	1.25	43.5%	1.07	39.7%	1.17	43.1%	1.0
Medical Assistance	\$37,257,013	7.9%	11.2%	0.71	9.4%	0.84	12.1%	0.65	7.5%	1.0
Commercial	\$77,564,437	16.4%	14.9%	1.10	15.9%	1.04	13.1%	1.25	17.0%	0.9
Charity Care	\$1,364,222	0.3%	0.7%	0.40	0.8%	0.35	0.8%	0.35	0.4%	0.6
Bad Debt	\$5,816,553	1.2%	0.8%	1.46	0.9%	1.38	1.2%	1.04	0.9%	1.3
All Other	\$6,887,456	1.5%	3.1%	0.47	1.8%	0.83	2.2%	0.65	1.6%	0.9
Total Deductions	\$347,646,100	73.7%	67.9%	1.09	72.2%	1.02	69.2%	1.07	70.5%	1.0
Other Revenue & Net Gains o										
Other Revenue as % of Tota		6.4%	6.4%	0.99	4.3%	1.48	3.8%	1.66	6.9%	0.92
Net Gains/Losses as % of N		157.6%	11.1%	14.24	N/A	N/A	15.2%	10.34	276.7%	0.57
Expenses as % of Total Exper										
Salary/Fringe Benefits	\$58,253,960	47.2%	41.6%	1.14	38.8%	1.22	40.1%	1.18	48.4%	0.98
Supplies & Services	\$58,757,882	47.6%	52.7%	0.90	53.3%	0.89	54.4%	0.88	45.6%	1.04
Capital Component	\$6,343,975	5.1%	5.7%	0.90	7.9%	0.65	5.5%	0.94	5.9%	0.87
Fiscal Statistics										
Operating Margin (%)		6.8%	6.4%	1.07	9.2%	0.74	5.0%	1.36	10.9%	0.62
Total Hospital Net Income (%	6)	-14.5%	7.1%	N/A	8.1%	N/A	5.8%	N/A	-7.4%	1.9
Return on Equity (%)	-,	-18.4%	3.1%	N/A	4.9%	N/A	2.3%	N/A	-10.5%	1.76
Current Ratio		2.7	2.9	0.94	12.4	0.22	2.8	0.96	1.5	1.8
Days in Net Patient Accounts	s Receivable	45.5	85.9	0.53	50.4	0.90	86.5	0.53	48.6	0.94
Average Payment Period		18.1	125.5	0.14	31.3	0.58	128.9	0.14	35.3	0.5
Equity Financing (%)		93.1%	57.8%	1.61	85.9%	1.08	62.5%	1.49	84.8%	1.10
Long-Term Debt to Equity Ra	atio	0.0	0.4	N/A	0.1	N/A	0.3	N/A	0.0	N/A
Times Interest Earned	atio	-7.7	12.0	N/A	8.8	N/A	12.9	N/A	-2.4	3.14
Total Asset Turnover		1.6	0.4	3.65	0.6	2.56	0.4	3.95	1.7	0.92
Average Age of Plant (Years	<b>)</b>	19.0	19.6	0.97	11.9	1.59	21.5	0.88	19.3	0.98
Increase (Decrease) Total N		-3.6%	3.9%	N/A	0.8%	N/A	0.2%	N/A	5.9%	N/A
Outpatient Gross Revenue (		64.0%	67.6%	0.95	68.7%	0.93	74.2%	0.86	59.5%	1.08
Net Revenue Statistics	7. 5. 19.a. 5. 1.7					9.99		9.99.		
Inpatient Net Revenue per D	)ischarge	\$12,511	\$19,469	0.64	\$14,690	0.85	\$12,524	1.00	\$14,072	0.89
Inpatient Net Revenue per D		\$3,173	\$3,859	0.82	\$3,206	0.99	\$2,770	1.15	\$3,616	0.88
Outpatient Net Revenue per	•	\$819	\$875	0.94	\$746	1.10	\$766	1.07	\$835	0.98
		;	1		Ψίτο	;			d Balances	0.00
Income State	\$471,564,368	Cook & Co		sets	¢67.020	Curro		illes & Fun		E 070 NN
Gross Patient Revenue (GPR)			sh Equivalents t Receivables		-\$67,028 \$15,446,760		nt Liabilities		ф;	5,878,000
Less Deductions	\$347,646,100				\$15,446,760		Term Debt			\$(
Net Patient Revenue	\$123,918,268	Other Rece	ervables		\$66,941		Liabilities		Φ.	\$( 5 979 000
Plus Other Revenue	\$8,420,327	lond Dull-	lingo 9 Egyinnes	at (NIat)	¢60 047 540	Sub	total		\$:	5,878,000
Total Revenue	\$132,338,594		lings & Equipmer	ii (ivei)	\$69,017,519	: ! Henr	stricted Coad De	lanca	<b>ф</b> -7-	0 000 000
Less Expenses	\$123,355,817	Other Asse	เร		\$419,808		stricted Fund Bala		\$7	9,006,000
Non-Operating Gains/Losses	-\$24,586,777	Tatel A	_		<b>#04.004.000</b>		icted Fund Bala		<b>^</b>	\$166,000
Net Income	-\$15,604,000	Total Asset	S		\$84,884,000	iotal	Liabilities & Fur	iu baiance	\$84	4,884,000

#### 308 Marshfield Medical Center-Weston

3400 Ministry Parkway Weston, WI 54476 715-393-3000

Fiscal Year: Type:

Control:

01/01 to 12/31

GMS

General Medical & Surgical Other Not-For-Profit

County: Analysis Area:

Marathon North Central (6)

,		
Volume	Group:	6

		All GMS Ho	ospitals	-	Analysis Area 6		Volume Group 6		. 2022		
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio		
	1 1 2020	Value	ratio	Value	ratio	Value	rtatio	1 1 2022	Tatio		
Occupancy Rate (%) Adult Medical-Surgical	114.5%	61.5%	1.86	56.9%	2.01	62.5%	1.83	116.8%	0.98		
Obstetrics	120.5%	41.1%	2.93	33.7%	0.07	35.5%	3.40	48.5%	2.49		
Pediatrics	0.0%	67.0%	2.93 N/A	64.1%	0.07 N/A	90.3%	N/A	0.0%	2.49 N/A		
Total Hospital	143.4%	61.6%	2.33	51.1%	2.81	61.3%	2.34	112.2%	1.28		
Average Census (Patients)	143.4 /0	01.070	2.33		4.01	01.370	2.34	<u>      2,</u> 270	1.40		
Adult Medical-Surgical	16.0	24.9	0.64	14.9	1.08	27.9	0.57	19.9	0.81		
Obstetrics	2.4	5.0	0.48	3.0	0.79	4.2	0.58	2.4	0.99		
Pediatrics	0.0	1.7	N/A	2.6	N/A	3.6	N/A	0.0	N/A		
Total Hospital	48.8	44.9	1.09	28.6	1.70	54.3	0.90	51.6	0.94		
Average Length of Stay (Days)											
Adult Medical-Surgical	5.5	4.5	1.21	4.7	1.18	4.4	1.24	5.3	1.04		
Obstetrics	2.0	2.4	0.84	2.4	0.86	2.4	0.85	2.1	0.99		
Pediatrics	0.0	3.8	N/A	4.1	N/A	3.4	N/A	0.0	N/A		
Total Hospital	4.6	4.9	0.95	4.1	1.11	4.7	0.98	4.7	0.97		
Surgical Operations		<del></del>	0.00				0.00				
Inpatient	898	989	0.91	1,050	0.85	1,120	0.80	1,041	0.86		
Outpatient	2,364	4,208	0.56	4,075	0.58	5,321	0.44	2,284	1.04		
Inpatient as % of All Surgeries	27.5%	19.0%	1.45	20.5%	1.34	17.4%	1.58	31.3%	0.88		
Outpatient Visits											
Non-Emergency Visits	106,504	131,799	0.81	89,194	1.19	201,183	0.53	117,079	0.91		
Emergency Visits	15,439	16,822	0.92	12,167	1.27	23,507	0.66	14,446	1.07		
Full-Time Equivalents (FTEs)											
Administrators	0.0	17.5	N/A	21.2	N/A	18.1	N/A	1.0	0.00		
Nurses, Licensed	265.7	232.9	1.14	219.5	1.21	312.2	0.85	282.1	0.94		
Ancillary Nursing Personnel	31.2	42.6	0.73	62.9	0.50	44.9	0.70	34.8	0.90		
All Other Personnel	435.5	453.0	0.96	424.5	1.03	592.5	0.74	453.1	0.96		
Total FTEs	732.5	746.0	0.98	728.1	1.01	967.7	0.76	771.1	0.95		
FTEs per 100 Patient Census (Adjusted)											
Administrators	0.0	12.3	N/A	16.3	N/A	9.7	N/A	0.5	0.00		
Nurses, Licensed	150.1	163.8	0.92	168.3	0.89	167.7	0.89	155.1	0.97		
Ancillary Nursing Personnel	17.6	30.0	0.59	48.2	0.37	24.1	0.73	19.1	0.92		
All Other Personnel	245.9	318.6	0.77	325.5	0.76	318.3	0.77	249.1	0.99		
Total FTEs	413.6	524.6	0.79	558.3	0.74	519.9	0.80	424.0	0.98		
Total Hasnital:	Contract with:		NA11		da.a. Da.ala.a		Modicare certified Swing Rode: Newborn Nu				

lotal Hospital:	
Beds Set Up & Staffed	34
Discharges	3,872
Inpatient Days	17,795

Contract with: Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

Yes Yes Medicare-certified Swing Beds: Average Beds Used Discharges Inpatient Days

Newborn Nursery: 0 Bassinets 0 424 Total Births 0 Newborn Days 790

1

#### 308 Marshfield Medical Center-Weston

Weston, WI 54476

Weston, Wi 34470		Beds Set Up & Staffed				Average Census	Average Length of Stay
Inpatient Service Area	Level of Service*	12/31/2023	Discharges & Transfers**	Patient Days of Care	Occupancy Rate (%)	(Patients)	(Days)
General Medical-Surgical	OCIVICO	12/01/2020	Hansicis	or oarc	rtate (70)	(i dicito)	(Days)
Adult Medical-Surgical, Acute	1	14	1,063	5,852	114.5%	16.0	5.5
Orthopedic	2	0	1,005	0,002	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute		0	0		0.0%	0.0	0.0
Obstetrics	1	2	432	880	120.5%	2.4	2.0
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU		<del>.</del>	<del>.</del>			9.9	
Medical-Surgical Intensive Care	1	6	690	3,872	176.8%	10.6	5.6
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	3	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	2	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	_ 1	12	1,663	7,191	164.2%	19.7	4.3
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	0	0	0.0	Surgical Personnel		15	3	16.8
Physicians & Dentists	42	36	46.5	Radiological Services Personnel		34	2	35.0
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		16	7	17.7
Dental Hygienists	0	0	0.0	Occupational Therapists		3	1	3.0
Registered Nurses	207	88	242.9	Occupational Therapy Assistants/Aides		0	1	0.9
Certified Nurse Midwives	0	0	0.0	Physical Therapists		1	8	5.4
Licensed Practical Nurses	0	1	0.0	Physical Therapy Assistants/Aides		0	0	0.0
Ancillary Nursing Personnel	21	36	31.2	Recreational Therapists		0	0	0.0
Physician Assistants	12	3	12.8	Dietitians & Nutritionists		2	5	3.7
Nurse Practitioners	11	2	11.4	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	9	4	11.5	Social Workers		0	1	8.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		115	52	133.2
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		89	16	89.6
Pharmacy Personnel	17	8	19.4					
Clinical Laboratory Personnel	16	3	16.7		Total	641	284	732.5

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 308 Marshfield Medical Center-Weston

Weston, WI 54476			All GMS Hos	spitals	Analysis Are	a	Volume Gr	roup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	6 Value	Ratio	6 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$351,064,954	59.6%	48.2%	1.24	51.9%	1.15	44.9%	1.33	58.2%	1.02
Medical Assistance	\$63,274,717	10.7%	14.2%	0.76	13.6%	0.79	18.0%	0.60	10.7%	1.00
Commercial	\$149,632,500	25.4%	32.4%	0.78	28.8%	0.88	32.5%	0.78	26.3%	0.97
All Other	\$25,542,020	4.3%	5.2%	0.83	5.7%	0.76	4.6%	0.95	4.8%	0.91
Deductions as % of Total Gro	ss Patient Revenue									
Medicare	\$284,607,506	48.3%	37.1%	1.30	38.3%	1.26	35.8%	1.35	43.4%	1.11
Medical Assistance	\$56,723,246	9.6%	11.2%	0.86	10.8%	0.89	14.0%	0.69	9.7%	0.99
Commercial	\$62,791,683	10.7%	14.9%	0.71	10.2%	1.05	13.9%	0.77	8.9%	1.19
Charity Care	\$1,644,223	0.3%	0.7%	0.38	0.5%	0.58	0.5%	0.52	0.5%	0.58
Bad Debt	\$7,138,786	1.2%	0.8%	1.43	0.7%	1.81	0.8%	1.46	1.1%	1.15
All Other	\$18,803,807	3.2%	3.1%	1.02	3.7%	0.86	2.9%	1.11	3.6%	0.89
Total Deductions	\$431,709,251	73.2%	67.9%	1.08	64.1%	1.14	67.9%	1.08	67.1%	1.09
Other Revenue & Net Gains of										
Other Revenue as % of Tota		0.5%	6.4%	0.08	3.3%	0.15	6.1%	0.08	0.4%	1.26
Net Gains/Losses as % of N	let Income	0.0%	11.1%	N/A	43.0%	N/A	10.0%	N/A	0.0%	N/A
Expenses as % of Total Expe										
Salary/Fringe Benefits	\$78,243,613	52.3%	41.6%	1.26	38.8%	1.35	43.9%	1.19	48.3%	1.08
Supplies & Services	\$64,835,210	43.3%	52.7%	0.82	56.2%	0.77	49.1%	0.88	47.8%	0.91
Capital Component	\$6,567,487	4.4%	5.7%	0.76	4.9%	0.89	6.9%	0.63	3.9%	1.12
Fiscal Statistics										
Operating Margin (%)		5.7%	6.4%	0.89	1.4%	3.95	7.1%	0.80	18.0%	0.31
Total Hospital Net Income (9	%)	5.7%	7.1%	0.80	2.5%	2.28	7.8%	0.72	18.0%	0.31
Return on Equity (%)	,	0.3%	3.1%	0.10	0.6%	0.56	2.1%	0.15	1.1%	0.29
Current Ratio		0.9	2.9	0.31	1.0	0.86	2.2	0.40	1.5	0.59
Days in Net Patient Account	s Receivable	626.0	85.9	7.28	174.2	3.59	119.9	5.22	665.0	0.94
Average Payment Period		1,721.0	125.5	13.71	378.0	4.55	229.7	7.49	1,024.0	1.68
Equity Financing (%)		31.3%	57.8%	0.54	34.7%	0.90	53.3%	0.59	37.8%	0.83
Long-Term Debt to Equity R	atio	1.3	0.4	3.31	1.1	1.14	0.5	2.65	1.2	1.09
Times Interest Earned		0.0	12.0	N/A	5.7	N/A	9.1	N/A	28,663.8	N/A
Total Asset Turnover		0.1	0.4	0.13	0.2	0.25	0.3	0.21	0.1	0.92
Average Age of Plant (Years	s)	158.9	19.6	8.12	39.8	3.99	25.3	6.29	161.4	0.98
Increase (Decrease) Total N		-13.1%	3.9%	N/A	3.0%	N/A	4.1%	N/A	-3.8%	3.42
Outpatient Gross Revenue (		74.5%	67.6%	1.10	73.4%	1.01	71.5%	1.04	73.2%	1.02
Net Revenue Statistics										
Inpatient Net Revenue per [	Discharge	\$10,133	\$19,469	0.52	\$16,243	0.62	\$18,306	0.55	\$11,486	0.88
Inpatient Net Revenue per [		\$2,378	\$3,859	0.62	\$3,215	0.74	\$3,976	0.60	\$2,573	0.92
Outpatient Net Revenue per	-	\$1,031	\$875	1.18	\$1,234	0.84	\$752	1.37	\$1,076	0.96
Income Stat		:		sets		:		-	d Balances	
Gross Patient Revenue (GPR)	\$589,514,191	Cash & Ca	sh Equivalents		-\$12,808,371	Curre	nt Liabilities			5,370,414
Less Deductions	\$431,709,251		Receivables		\$270,627,028	Long-	Term Debt			2,290,701
Net Patient Revenue	\$157,804,940	Other Rece			\$219,577,908		Liabilities			,289,257
Plus Other Revenue	\$805,017	1			, .,,		total			9,950,372
Total Revenue	\$158,609,960	Land, Build	lings & Equipmen	nt (Net)	\$1,113,004,986	:			,,,,,	. ,
Less Expenses	\$149,646,310	Other Asse		` '	\$1,293,275,930	Unres	stricted Fund Ba	lance	\$903	3,727,111
Non-Operating Gains/Losses	\$0				. , , -,		icted Fund Balaı			5,027,856
Net Income	\$8,963,650	Total Asset	S		\$2,883,677,481		Liabilities & Fun			3,677,483
	+ -,, 300				. , , ,				<b>+</b> =, <b>300</b>	, , ,

# 152 Gundersen Tri-County Hospital and Clinics

18601 Lincoln Street Whitehall, WI 54773 715-538-4361

Discharges

Inpatient Days

197

897

Fiscal Year: Type:

Control:

10/01 to 09/30 GMS County: Analysis Area: Volume Group: Trempealeau Southwestern (5B)

Critical Access Hospital

Other Not-For-Profit

		All GMS Ho	ospitals	Analysis 5B	Area	Volume G 1	roup	FY 2023 vs	. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	10.2%	61.5%	0.17	47.2%	0.21	13.7%	0.74	18.0%	0.56
Obstetrics	0.0%	41.1%	N/A	53.6%	N/A	0.0%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	32.3%	N/A	95.3%	N/A	0.0%	N/A
Total Hospital	13.7%	61.6%	0.22	51.9%	0.26	19.0%	0.72	25.9%	0.53
Average Census (Patients)									
Adult Medical-Surgical	1.8	24.9	0.07	17.2	0.11	1.7	1.08	2.7	0.68
Obstetrics	0.0	5.0	N/A	4.4	N/A	0.0	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	0.6	N/A	0.3	N/A	0.0	N/A
Total Hospital	2.5	44.9	0.05	28.6	0.09	2.5	0.99	3.9	0.63
Average Length of Stay (Days)									
Adult Medical-Surgical	3.7	4.5	0.82	3.7	1.02	3.5	1.07	5.4	0.69
Obstetrics	0.0	2.4	N/A	2.0	N/A	0.0	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	2.4	N/A	3.2	N/A	0.0	N/A
Total Hospital	4.6	4.9	0.94	4.2	1.08	4.4	1.03	7.6	0.60
Surgical Operations									
Inpatient	0	989	N/A	840	N/A	63	N/A	0	N/A
Outpatient	179	4,208	0.04	3,492	0.05	1,640	0.11	147	1.22
Inpatient as % of All Surgeries	0.0%	19.0%	N/A	19.4%	N/A	3.7%	N/A	0.0%	N/A
Outpatient Visits									
Non-Emergency Visits	28,500	131,799	0.22	137,645	0.21	15,186	1.88	41,242	0.69
Emergency Visits	3,772	16,822	0.22	15,585	0.24	3,910	0.96	4,290	0.88
Full-Time Equivalents (FTEs)									
Administrators	0.0	17.5	N/A	13.0	N/A	1.9	N/A	0.0	N/A
Nurses, Licensed	33.5	232.9	0.14	152.9	0.22	31.3	1.07	33.7	0.99
Ancillary Nursing Personnel	21.6	42.6	0.51	23.1	0.93	6.3	3.43	24.6	0.88
All Other Personnel	112.1	453.0	0.25	424.9	0.26	60.7	1.85	84.7	1.32
Total FTEs	167.1	746.0	0.22	613.9	0.27	100.2	1.67	143.1	1.17
FTEs per 100 Patient Census (Adjusted)									
Administrators	0.0	12.3	N/A	7.6	N/A	12.8	N/A	0.0	N/A
Nurses, Licensed	235.5	163.8	1.44	89.3	2.64	213.7	1.10	206.1	1.14
Ancillary Nursing Personnel	152.1	30.0	5.07	13.5	11.24	43.1	3.53	150.4	1.01
All Other Personnel	789.2	318.6	2.48	248.3	3.18	414.9	1.90	517.3	1.53
Total FTEs	1,176.8	524.6	2.24	358.8	3.28	684.6	1.72	873.8	1.35
Total Hospital:	Contract with:			care-certified Sy				Nursery:	
Beds Set Up & Staffed 18	Health Maintenance	Ves	Α	verage Beds Us	ed	0	Bassii	nets	0

Yes

Yes

Organization (HMO)

Organization (PPO)

Preferred Provider

Discharges

Inpatient Days

100

2,202

**Total Births** 

Newborn Days

0

0

# 152 Gundersen Tri-County Hospital and Clinics

Whitehall, WI 54773

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	09/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	18	179	667	10.2%	1.8	3.7
Orthopedic	5	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	5	0	0	0	0.0%	0.0	0.0
Hospice	4	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	5	0	0	0	0.0%	0.0	0.0
Obstetrics	5	0	0	0	0.0%	0.0	0.0
Psychiatric	5	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	5	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	5	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	2	0	15	230	0.0%	0.6	15.3
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number		Num	nber	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation	Full-	Гіте	Part-Time	FTE
Administrators/Assistant Administrators	0	0	0.0	Surgical Personnel		0	2	0.6
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		5	2	6.1
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		0	1	8.0
Dental Hygienists	0	0	0.0	Occupational Therapists		0	3	1.7
Registered Nurses	20	23	29.5	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		2	2	3.1
Licensed Practical Nurses	1	0	1.0	Physical Therapy Assistants/Aides		2	0	2.0
Ancillary Nursing Personnel	16	7	21.6	Recreational Therapists		1	2	2.4
Physician Assistants	3	1	3.0	Dietitians & Nutritionists		1	0	1.0
Nurse Practitioners	3	0	3.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		2	1	2.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		8	10	12.2
Health Info Mgmt-Administrators/Technicians	4	1	4.7	All Other Personnel	4	7	24	58.5
Pharmacy Personnel	1	3	2.3					
Clinical Laboratory Personnel	1	7	6.2		Total 12	1	92	167.1

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 152 Gundersen Tri-County Hospital and Clinics

Whitehall, WI 54773			All GMS Hos	spitals	Analysis Are	ea	Volume Gr	oup	FY 2023 vs	s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	5B Value	Ratio	1 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$24,550,918	51.4%	48.2%	1.07	47.0%	1.10	44.4%	1.16	49.2%	1.05
Medical Assistance	\$6,920,100	14.5%	14.2%	1.02	10.2%	1.42	14.1%	1.02	14.2%	1.02
Commercial	\$13,815,895	28.9%	32.4%	0.89	34.4%	0.84	37.2%	0.78	30.1%	0.96
All Other	\$2,440,285	5.1%	5.2%	0.98	8.4%	0.61	4.3%	1.20	6.5%	0.78
Deductions as % of Total Gro										
Medicare	\$8,024,873	16.8%	37.1%	0.45	34.0%	0.49	25.2%	0.67	18.3%	0.92
Medical Assistance	\$4,788,264	10.0%	11.2%	0.90	8.1%	1.23	10.0%	1.00	9.5%	1.06
Commercial	\$5,330,370	11.2%	14.9%	0.75	15.7%	0.71	12.1%	0.93	11.8%	0.94
Charity Care	\$748,228	1.6%	0.7%	2.15	1.1%	1.45	0.3%	4.68	1.4%	1.16
Bad Debt	\$226,776	0.5%	0.8%	0.56	0.9%	0.53	0.8%	0.57	1.0%	0.48
All Other	\$599,063	1.3%	3.1%	0.40	6.3%	0.20	3.5%	0.36	2.0%	0.62
Total Deductions	\$19,717,574;	41.3%	67.9%	0.61	66.1%	0.63	51.9%	0.80	44.0%	0.94
Other Revenue & Net Gains o										
Other Revenue as % of Tota		5.4%	6.4%	0.84	22.5%	0.24	3.9%	1.36	4.4%	1.21
Net Gains/Losses as % of N		N/A	11.1%	N/A	110.0%	N/A	5.4%	N/A	N/A	N/A
Expenses as % of Total Exper				! \$77.5		! !!!!		! \\//.\		!*//
Salary/Fringe Benefits	\$15,581,528	48.5%	41.6%	1.17	54.1%	0.90	47.1%	1.03	57.4%	0.84
Supplies & Services	\$12,486,214;	38.8%	52.7%	0.74	41.9%	0.93	43.9%	0.88	39.6%	0.98
Capital Component	\$4,089,542	12.7%	5.7%	2.21	4.0%	3.19	9.0%	1.42	3.0%	4.25
Fiscal Statistics	ψ4,009,3421	12.7.70		4:4:	4.070		9.070	!:74		4.29.
Operating Margin (%)		-8.6%	6.4%	N/A	-0.2%	42.44	7.7%	N/A	-6.6%	1.31
Total Hospital Net Income (%	۷)	-6.6%	7.1%	N/A N/A	2.0%	N/A	8.1%	N/A	-6.0%	1.10
·	<sup>(0)</sup>				1.6%	N/A				
Return on Equity (%) Current Ratio		-3.1%	3.1%	N/A 0.67	31.1	0.06	8.5% 2.4	N/A	-2.5%	1.24
	a Dagaiyahla	1.9 72.0	2.9	0.87			60.0	0.79	6.5 63.2	0.29 1.14
Days in Net Patient Account	s Receivable		85.9		60.3	1.19		1.20		
Average Payment Period		85.3	125.5	0.68	10.3	8.29	45.4	1.88	36.0	2.37
Equity Financing (%)	•	27.8%	57.8%	0.48	87.7%	0.32	37.9%	0.73	31.7%	0.88
Long-Term Debt to Equity R	atio	2.2	0.4	5.69	0.1	39.94	1.0	2.17	2.0	1.10
Times Interest Earned		-79.6	12.0	N/A	12.7	N/A	7.3	N/A	-46.0	1.73
Total Asset Turnover		0.5	0.4	1.06	0.8	0.57	1.0	0.43	0.4	1.12
Average Age of Plant (Years		1.2	19.6	0.06	10.0	0.12	5.6	0.21	20.7	0.06
Increase (Decrease) Total N		14.2%	3.9%	3.60	-2.2%	N/A	7.6%	1.88	4.0%	3.58
Outpatient Gross Revenue (	% of Total GPR)	82.7%	67.6%	1.22	82.8%	1.00	83.4%	0.99	83.9%	0.99
Net Revenue Statistics										
Inpatient Net Revenue per D		\$22,211	\$19,469	1.14	\$19,060	1.17	\$20,257	1.10	\$20,214	1.10
Inpatient Net Revenue per D		\$2,106	\$3,859	0.55	\$4,078	0.52	\$3,306	0.64	\$2,053	1.03
Outpatient Net Revenue per	Visit	\$664	\$875	0.76	\$880	0.75	\$992	0.67	\$427	1.55
Income State	ement		As	sets			Liabili	ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$47,727,198	Cash & Ca	sh Equivalents		\$8,113,730	Curre	nt Liabilities		\$6	6,578,618
_ess Deductions	\$19,717,574		Receivables		\$5,522,315	Long-	Term Debt			),561,241
Net Patient Revenue	\$28,009,624	Other Rece	eivables		\$1,626,506		· Liabilities			\$88,580
Plus Other Revenue	\$1,590,141					Sub	ototal		\$47	7,228,439
Total Revenue	\$29,599,764	Land, Build	lings & Equipmen	nt (Net)	\$47,143,956				7	, -,
Less Expenses	\$32,157,284	Other Asse	•	` '/	\$3,010,664	Unres	stricted Fund Ba	lance	\$18	3,188,732
Non-Operating Gains/Losses	\$560,043				+ -,0 .0,00 !		icted Fund Balaı		<b>4.0</b>	\$0
Net Income	-\$1,997,477	Total Asset	s		\$65,417,171		Liabilities & Fun		\$65	5,417,171
1101 11001110	Ψ1,001,-111	10101710301	-		ΨΟΟ, ΤΙΙ, ΙΙΙ	iotai	LIGDINGOO G I UII	a Dalarioc	ψυυ	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

#### 153 ThedaCare Medical Center - Wild Rose

608

Organization (PPO)

Yes

Preferred Provider

Box 243, 601 Grove Avenue Wild Rose, WI 54984 920-622-3257

Inpatient Days

Fiscal Year: 01/01 to 12/31

Type: GMS

Control:

Critical Access Hospital Other Not-For-Profit

County: Analysis Area:

903

Newborn Days

0

Waushara Lake Winnebago (3)

Volume Group:

		All GMS Ho	ospitals	Analysis 3	Area	Volume G	roup	FY 2023 v	s. 2022
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	13.3%	61.5%	0.22	60.2%	0.22	13.7%	0.97	6.4%	2.08
Obstetrics	0.0%	41.1%	N/A	34.1%	N/A	0.0%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	39.5%	N/A	95.3%	N/A	0.0%	N/A
Total Hospital	13.9%	61.6%	0.23	57.4%	0.24	19.0%	0.73	6.6%	2.12
Average Census (Patients)									
Adult Medical-Surgical	1.6	24.9	0.06	23.5	0.07	1.7	0.94	1.6	1.00
Obstetrics	0.0	5.0	N/A	4.7	N/A	0.0	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	0.5	N/A	0.3	N/A	0.0	N/A
Total Hospital	1.7	44.9	0.04	34.4	0.05	2.5	0.67	1.6	1.02
Average Length of Stay (Days)									
Adult Medical-Surgical	3.8	4.5	0.84	4.0	0.95	3.5	1.10	3.4	1.11
Obstetrics	0.0	2.4	N/A	2.4	N/A	0.0	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	3.3	N/A	3.2	N/A	0.0	N/A
Total Hospital	3.8	4.9	0.79	4.2	0.91	4.4	0.86	3.5	1.11
Surgical Operations									
Inpatient	0	989	N/A	966	N/A	63	N/A	0	N/A
Outpatient	109	4,208	0.03	5,983	0.02	1,640	0.07	83	1.31
Inpatient as % of All Surgeries	0.0%	19.0%	N/A	13.9%	N/A	3.7%	N/A	0.0%	N/A
Outpatient Visits									
Non-Emergency Visits	13,900	131,799	0.11	87,094	0.16	15,186	0.92	14,362	0.97
Emergency Visits	4,300	16,822	0.26	15,140	0.28	3,910	1.10	4,198	1.02
Full-Time Equivalents (FTEs)									
Administrators	1.0	17.5	0.06	11.2	0.09	1.9	0.53	1.0	1.00
Nurses, Licensed	13.7	232.9	0.06	165.8	0.08	31.3	0.44	20.7	0.66
Ancillary Nursing Personnel	0.0	42.6	N/A	14.8	N/A	6.3	N/A	1.0	0.00
All Other Personnel	41.5	453.0	0.09	252.7	0.16	60.7	0.68	39.6	1.05
Total FTEs	56.2	746.0	0.08	444.5	0.13	100.2	0.56	62.3	0.90
FTEs per 100 Patient Census (Adjusted	)				4.00		0.00		
Administrators	10.3	12.3	0.84	9.5	1.09	12.8	0.80	10.2	1.01
Nurses, Licensed	141.1	163.8	0.86	140.0	1.01	213.7	0.66	212.1	0.67
Ancillary Nursing Personnel	0.0	30.0	N/A	12.5	N/A	43.1	N/A	10.2	0.00
All Other Personnel	427.5	318.6	1.34	213.4	2.00	414.9	1.03	405.8	1.05
Total FTEs	579.0	524.6	1.10	375.4	1.54	684.6	0.85	638.4	0.91
Total Hospital:	Contract with:			care-certified S				Nursery:	
Beds Set Up & Staffed 12	Health Maintenance	. Yes		verage Beds Us	ed	3	Bassi		0
Discharges 159	Organization (HMO	) 103	D	ischarges		69	Total	Births	0

Inpatient Days

#### 153 ThedaCare Medical Center - Wild Rose

Wild Rose, WI 54984

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	12/31/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	12	152	581	13.3%	1.6	3.8
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	2	0	7	27	0.0%	0.1	3.9
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	5	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	5	0	0	0	0.0%	0.0	0.0
Cardiac Intensive Unit	5	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	5	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	5	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	5	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	5	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	1	0	1.0	Surgical Personnel		0	0	0.0
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		5	2	5.2
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		1	1	1.1
Dental Hygienists	0	0	0.0	Occupational Therapists		0	0	0.0
Registered Nurses	11	6	13.2	Occupational Therapy Assistants/Aides		0	0	0.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		1	0	1.0
Licensed Practical Nurses	0	1	0.5	Physical Therapy Assistants/Aides		0	0	0.0
Ancillary Nursing Personnel	0	0	0.0	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		1	0	1.0
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		11	6	13.5
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		10	9	13.6
Pharmacy Personnel	0	1	0.1					
Clinical Laboratory Personnel	6	0	6.0		Total	47	26	56.2

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### 153 ThedaCare Medical Center - Wild Rose

Wild Rose, WI 54984			All GMS Ho	spitals	Analysis Are	ea	Volume G	roup	FY 2023 v	/s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	3 Value	Ratio	1 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	I Gross Patient Revenue									
Medicare	\$17,591,277	53.1%	48.2%	1.10	49.9%	1.07	44.4%	1.20	51.4%	1.03
Medical Assistance	\$5,131,805	15.5%	14.2%	1.09	11.2%	1.38	14.1%	1.10	15.5%	1.00
Commercial	\$9,568,470	28.9%	32.4%	0.89	35.7%	0.81	37.2%	0.78	30.4%	0.95
All Other	\$824,604	2.5%	5.2%	0.48	3.1%	0.79	4.3%	0.58	2.7%	0.92
Deductions as % of Total Gro	oss Patient Revenue									
Medicare	\$10,084,731	30.5%	37.1%	0.82	36.8%	0.83	25.2%	1.21	29.3%	1.04
Medical Assistance	\$4,043,984	12.2%	11.2%	1.09	8.8%	1.39	10.0%	1.22	13.2%	0.93
Commercial	\$3,679,095	11.1%	14.9%	0.74	16.3%	0.68	12.1%	0.92	10.6%	1.05
Charity Care	\$223,148	0.7%	0.7%	0.92	0.8%	0.87	0.3%	2.01	0.8%	0.88
Bad Debt	\$753,652	2.3%	0.8%	2.69	0.7%	3.07	0.8%	2.73	3.0%	0.77
All Other	\$317,062	1.0%	3.1%	0.31	1.8%	0.54	3.5%	0.28	0.9%	1.01
Total Deductions	\$19,101,672	57.7%	67.9%	0.85	65.2%	0.88	51.9%	1.11	57.8%	1.00
Other Revenue & Net Gains										
Other Revenue as % of Tot		0.3%	6.4%	0.05	2.4%	0.12	3.9%	0.08	4.9%	0.06
Net Gains/Losses as % of I	Net Income	0.0%	11.1%	N/A	16.2%	N/A	5.4%	N/A	0.0%	N/A
Expenses as % of Total Expe	enses									
Salary/Fringe Benefits	\$8,604,268	65.8%	41.6%	1.58	38.2%	1.72	47.1%	1.40	63.5%	1.04
Supplies & Services	\$3,890,366	29.7%	52.7%	0.56	56.2%	0.53	43.9%	0.68	32.1%	0.93
Capital Component	\$585,746	4.5%	5.7%	0.78	5.6%	0.79	9.0%	0.50	4.4%	1.02
Fiscal Statistics										
Operating Margin (%)		6.9%	6.4%	1.09	11.1%	0.63	7.7%	0.90	2.4%	2.91
Total Hospital Net Income (	(%)	6.9%	7.1%	0.98	13.0%	0.54	8.1%	0.85	2.4%	2.91
Return on Equity (%)	,	11.3%	3.1%	3.71	9.2%	1.23	8.5%	1.33	4.3%	2.63
Current Ratio		169.8	2.9	59.11	27.3	6.21	2.4	70.33	-17.7	N/A
Days in Net Patient Accoun	its Receivable	49.1	85.9	0.57	50.2	0.98	60.0	0.82	51.1	0.96
Average Payment Period		8.0	125.5	0.01	13.9	0.06	45.4	0.02	-6.2	N/A
Equity Financing (%)		100.1%	57.8%	1.73	94.3%	1.06	37.9%	2.64	103.4%	0.97
Long-Term Debt to Equity F	Ratio	0.0	0.4	N/A	0.0	N/A	1.0	N/A	0.0	0.90
Times Interest Earned		0.0	12.0	N/A	761.1	N/A	7.3	N/A	0.0	N/A
Total Asset Turnover		1.6	0.4	3.82	0.7	2.34	1.0	1.56	1.8	0.91
Average Age of Plant (Year	rs)	7.5	19.6	0.38	8.8	0.85	5.6	1.33	6.1	1.22
Increase (Decrease) Total I	Net Patient Revenue	8.8%	3.9%	2.22	5.6%	1.56	7.6%	1.16	0.7%	13.06
Outpatient Gross Revenue	(% of Total GPR)	82.8%	67.6%	1.23	71.7%	1.16	83.4%	0.99	83.4%	0.99
Net Revenue Statistics										
Inpatient Net Revenue per	Discharge	\$10,287	\$19,469	0.53	\$13,116	0.78	\$20,257	0.51	\$8,674	1.19
Inpatient Net Revenue per	Day	\$1,515	\$3,859	0.39	\$3,156	0.48	\$3,306	0.46	\$1,426	1.06
Outpatient Net Revenue pe	er Visit	\$680	\$875	0.78	\$911	0.75	\$992	0.69	\$626	1.09
Income Sta	tement		As	sets		:	Liabili	ities & Fun	d Balances	
Gross Patient Revenue (GPR)	\$33,116,154	Cash & Ca	sh Equivalents		\$2,886,610	Curre	nt Liabilities			\$29,254
Less Deductions	\$19,101,672		t Receivables		\$1,884,340	Long-	Term Debt			-\$37,873
Net Patient Revenue	\$14,014,482	Other Rece	eivables		\$0	. •	· Liabilities			\$0
Plus Other Revenue	\$41,708	:			• •		ototal			-\$8,619
Total Revenue	\$14,056,190	: Land, Build	lings & Equipmer	nt (Net)	\$3,634,147	:				. ,
Less Expenses	\$13,080,380	Other Asse		` '	\$196,138	Unres	stricted Fund Ba	lance	9	88,609,856
Non-Operating Gains/Losses	\$0	:			. ,		icted Fund Bala		·	\$0
Net Income	\$975,810	Total Asset	S		\$8,601,235		Liabilities & Fur		9	88,601,237
	Ψ3.3,310		-		ψυ,ου i, <u>-</u> 00	· Otal			4	-,,-0

# 155 Aspirus Riverview Hospital and Clinics, Inc

410 Dewey Street, PO Box 8080 Wisconsin Rapids, WI 54495

715-423-6060

Discharges

Inpatient Days

2,475

9,985

Fiscal Year: Type:

Control:

07/01 to 06/30

Other Not-For-Profit

GMS

General Medical & Surgical

County: Analysis Area:

0

0

**Total Births** 

Newborn Days

503

812

Wood

North Central (6)

Volume Group: 6

		All GMS Ho	ospitals	Analysis .	Area	Volume G	roup	FY 2023	/s. 2022
				6		6			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	45.9%	61.5%	0.75	56.9%	0.81	62.5%	0.74	48.5%	0.95
Obstetrics	26.8%	41.1%	0.65	33.7%	0.09	35.5%	0.75	26.4%	1.02
Pediatrics	0.0%	67.0%	N/A	64.1%	N/A	90.3%	N/A	0.0%	N/A
Total Hospital	43.4%	61.6%	0.70	51.1%	0.85	61.3%	0.71	45.9%	0.95
Average Census (Patients)									
Adult Medical-Surgical	19.3	24.9	0.77	14.9	1.30	27.9	0.69	20.4	0.95
Obstetrics	2.9	5.0	0.59	3.0	0.97	4.2	0.70	2.9	1.02
Pediatrics	0.0	1.7	N/A	2.6	N/A	3.6	N/A	0.0	N/A
Total Hospital	27.4	44.9	0.61	28.6	0.96	54.3	0.50	28.9	0.95
Average Length of Stay (Days)									
Adult Medical-Surgical	4.4	4.5	0.97	4.7	0.95	4.4	1.00	5.0	0.88
Obstetrics	2.0	2.4	0.82	2.4	0.84	2.4	0.82	2.0	0.97
Pediatrics	0.0	3.8	N/A	4.1	N/A	3.4	N/A	0.0	N/A
Total Hospital	4.0	4.9	0.83	4.1	0.97	4.7	0.86	4.6	0.87
Surgical Operations									
Inpatient	631	989	0.64	1,050	0.60	1,120	0.56	619	1.02
Outpatient	5,314	4,208	1.26	4,075	1.30	5,321	1.00	4,960	1.07
Inpatient as % of All Surgeries	10.6%	19.0%	0.56	20.5%	0.52	17.4%	0.61	11.1%	0.96
Outpatient Visits					0.70				
Non-Emergency Visits	62,251	131,799	0.47	89,194	0.70	201,183	0.31	67,933	0.92
Emergency Visits	19,310	16,822	1.15	12,167	1.59	23,507	0.82	16,236	1.19
Full-Time Equivalents (FTEs)									
Administrators	18.1	17.5	1.03	21.2	0.85	18.1	1.00	25.0	0.72
Nurses, Licensed	114.4	232.9	0.49	219.5	0.52	312.2	0.37	188.0	0.61
Ancillary Nursing Personnel	11.2	42.6	0.26	62.9	0.18	44.9	0.25	16.9	0.66
All Other Personnel	196.5	453.0	0.43	424.5	0.46	592.5	0.33	245.9	0.80
Total FTEs	340.2	746.0	0.46	728.1	0.47	967.7	0.35	475.8	0.71
FTEs per 100 Patient Census (Adjusted)					0.70		4.00		
Administrators	11.9	12.3	0.97	16.3	0.73	9.7	1.22	16.2	0.74
Nurses, Licensed	75.6	163.8	0.46	168.3	0.45	167.7	0.45	122.1	0.62
Ancillary Nursing Personnel	7.4	30.0	0.25	48.2	0.15	24.1	0.31	11.0	0.67
All Other Personnel	129.9	318.6	0.41	325.5	0.40	318.3	0.41	159.7	0.81
Total FTEs	224.8	524.6	0.43	558.3	0.40	519.9	0.43	309.1	0.73
Total Hospital:	Contract with:			care-certified S	•	_		Nursery:	
Beds Set Up & Staffed 63	Health Maintenance	. Yes	A	verage Beds Us	ed	0	Bassi	nets	12

Yes

Yes

Organization (HMO)

Organization (PPO)

Preferred Provider

Discharges

Inpatient Days

# **155 Aspirus Riverview Hospital and Clinics, Inc** Wisconsin Rapids, WI 54495

·		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	42	1,596	7,044	45.9%	19.3	4.4
Orthopedic	2	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	2	0	0	0	0.0%	0.0	0.0
Hospice	4	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	5	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	1	11	542	1,075	26.8%	2.9	2.0
Psychiatric	2	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	2	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	1	10	338	1,866	51.1%	5.1	5.5
Cardiac Intensive Unit	2	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	2	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	2	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	4	0	0	0	0.0%	0.0	0.0
Other Intensive Care	4	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	18	1	18.1	Surgical Personnel		3	4	6.4
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		3	14	12.2
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		2	7	9.4
Dental Hygienists	0	0	0.0	Occupational Therapists		2	3	4.5
Registered Nurses	17	108	114.4	Occupational Therapy Assistants/Aides		1	0	1.0
Certified Nurse Midwives	0	0	0.0	Physical Therapists		3	6	8.3
Licensed Practical Nurses	0	0	0.0	Physical Therapy Assistants/Aides		0	4	4.4
Ancillary Nursing Personnel	0	20	11.2	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		0	1	1.1
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		16	25	37.1
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		59	38	85.7
Pharmacy Personnel	7	2	9.2					
Clinical Laboratory Personnel	7	3	10.3		Total	141	242	340.2

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

# 155 Aspirus Riverview Hospital and Clinics, Inc

Wisconsin Rapids, WI 54495	·		All GMS Hospitals		•	Analysis Area		Volume Group		s. 2022
Selected Financial Statistics		FY 2023	Value	Ratio	6 Value	Ratio	6 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total	Gross Patient Revenue									
Medicare	\$221,075,827	49.6%	48.2%	1.03	51.9%	0.96	44.9%	1.10	48.0%	1.03
Medical Assistance	\$66,034,718	14.8%	14.2%	1.04	13.6%	1.09	18.0%	0.82	15.4%	0.96
Commercial	\$135,208,236	30.3%	32.4%	0.94	28.8%	1.05	32.5%	0.93	31.2%	0.97
All Other	\$23,715,962	5.3%	5.2%	1.02	5.7%	0.93	4.6%	1.17	5.4%	0.99
Deductions as % of Total Gro										
Medicare	\$164,911,463	37.0%	37.1%	1.00	38.3%	0.97	35.8%	1.03	35.5%	1.04
Medical Assistance	\$52,808,451	11.8%	11.2%	1.06	10.8%	1.10	14.0%	0.84	11.8%	1.00
Commercial	\$41,379,867	9.3%	14.9%	0.62	10.2%	0.91	13.9%	0.67	8.4%	1.10
Charity Care	\$2,307,872	0.5%	0.7%	0.71	0.5%	1.08	0.5%	0.97	0.7%	0.71
Bad Debt	\$2,908,087	0.7%	0.8%	0.77	0.7%	0.98	0.8%	0.78	0.1%	5.44
All Other	\$16,611,209	3.7%	3.1%	1.19	3.7%	1.00	2.9%	1.29	4.0%	0.92
Total Deductions	\$280,926,949	63.0%	67.9%	0.93	64.1%	0.98	67.9%	0.93	60.6%	1.04
Other Revenue & Net Gains of	r Losses									
Other Revenue as % of Tota		1.6%	6.4%	0.24	3.3%	0.47	6.1%	0.26	3.0%	0.52
Net Gains/Losses as % of N	let Income	17.7%	11.1%	1.60	43.0%	0.41	10.0%	1.77	N/A	N/A
Expenses as % of Total Expenses	nses <sub>.</sub>									
Salary/Fringe Benefits	\$59,157,929	42.2%	41.6%	1.01	38.8%	1.09	43.9%	0.96	43.6%	0.97
Supplies & Services	\$72,326,754	51.6%	52.7%	0.98	56.2%	0.92	49.1%	1.05	48.8%	1.06
Capital Component	\$8,699,932	6.2%	5.7%	1.08	4.9%	1.26	6.9%	0.90	7.5%	0.82
Fiscal Statistics	•									
Operating Margin (%)		16.4%	6.4%	2.58	1.4%	11.48	7.1%	2.31	16.9%	0.97
Total Hospital Net Income (9	%)	19.3%	7.1%	2.71	2.5%	7.76	7.8%	2.46	11.7%	1.65
Return on Equity (%)		19.4%	3.1%	6.35	0.6%	35.02	2.1%	9.24	10.7%	1.81
Current Ratio		-3.8	2.9	N/A	1.0	N/A	2.2	N/A	9.8	N/A
Days in Net Patient Account	s Receivable	47.2	85.9	0.55	174.2	0.27	119.9	0.39	45.4	1.04
Average Payment Period		-18.4	125.5	N/A	378.0	N/A	229.7	N/A	8.5	N/A
Equity Financing (%)		75.9%	57.8%	1.31	34.7%	2.19	53.3%	1.42	70.2%	1.08
Long-Term Debt to Equity R	atio	0.3	0.4	0.86	1.1	0.30	0.5	0.69	0.4	0.89
Times Interest Earned		19.8	12.0	1.64	5.7	3.48	9.1	2.18	9.8	2.03
Total Asset Turnover		1.0	0.4	2.28	0.2	4.41	0.3	3.65	1.0	1.00
Average Age of Plant (Years	s)	18.8	19.6	0.96	39.8	0.47	25.3	0.74	13.5	1.40
Increase (Decrease) Total N		0.6%	3.9%	0.14	3.0%	0.19	4.1%	0.14	8.4%	0.07
Outpatient Gross Revenue (		81.9%	67.6%	1.21	73.4%	1.12	71.5%	1.15	81.2%	1.01
Net Revenue Statistics										
Inpatient Net Revenue per D	Discharge	\$10,598	\$19,469	0.54	\$16,243	0.65	\$18,306	0.58	\$12,187	0.87
Inpatient Net Revenue per D		\$2,627	\$3,859	0.68	\$3,215	0.82	\$3,976	0.66	\$2,635	1.00
Outpatient Net Revenue per		\$1,738	\$875	1.99	\$1,234	1.41	\$752	2.31	\$1,626	1.07
Income State	ement		As	sets		:	l iabili	ties & Fun	d Balances	
Gross Patient Revenue (GPR)	\$446,034,742	Cash & Ca	sh Equivalents	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	\$255,101	Curre	ent Liabilities	tioo a i aii		5,728,993
Less Deductions	\$280,926,949	Net Patient Receivables		\$21,361,315					1,102,982	
Net Patient Revenue	\$165,107,793	Other Rece			\$199,487		Liabilities			1,174,532
Plus Other Revenue	\$2,609,908	2.1.01 1.000	35.00		ψ100,107		ototal			1,548,521
Total Revenue	\$167,717,701	Land Build	lings & Equipmer	nt (Net)	\$71,503,949	Cur			- Ψ	1,010,021
Less Expenses	\$140,184,615	Other Asse		(1101)	\$78,937,607	Unres	stricted Fund Ba	lance	\$130	,708,936
Non-Operating Gains/Losses	\$5,925,262	5 0 1101 7 1330			ψι ο,σοι ,σοι		icted Fund Bala		Ψ100	\$0
Net Income	\$33,458,348	Total Asset	9		\$172,257,459		Liabilities & Fun		\$170	2,257,457
140t IIIOOIIIO	φυυ,+υυ,υ40	TOTAL MOSEL	J		Ψ112,201,409	iolai	LIGOIIIICS & L'UII	u Dalai ice	ψ172	-,201, <del>4</del> 01

# **156 Howard Young Medical Center** 240 Maple Street, PO Box 470 Woodruff, WI 54568

715-356-8000

Fiscal Year: 07/01 to 06/30

Control:

Type: GMS

General Medical & Surgical

Other Not-For-Profit

County: Oneida

Analysis Area: North Central (6)

Volume Group:

		All GMS Hospitals		Analysis Area		Volume Group		FY 2023 vs. 2022	
				6		2			
Selected Utilization Statistics	FY 2023	Value	Ratio	Value	Ratio	Value	Ratio	FY 2022	Ratio
Occupancy Rate (%)									
Adult Medical-Surgical	65.9%	61.5%	1.07	56.9%	1.16	19.5%	3.38	28.6%	2.30
Obstetrics	0.0%	41.1%	N/A	33.7%	N/A	12.6%	N/A	0.0%	N/A
Pediatrics	0.0%	67.0%	N/A	64.1%	N/A	0.0%	N/A	0.0%	N/A
Total Hospital	70.7%	61.6%	1.15	51.1%	1.39	19.6%	3.60	33.8%	2.10
Average Census (Patients)									
Adult Medical-Surgical	7.9	24.9	0.32	14.9	0.53	2.6	3.06	9.2	0.86
Obstetrics	0.0	5.0	N/A	3.0	N/A	0.5	N/A	0.0	N/A
Pediatrics	0.0	1.7	N/A	2.6	N/A	0.0	N/A	0.0	N/A
Total Hospital	12.0	44.9	0.27	28.6	0.42	2.9	4.17	14.2	0.85
Average Length of Stay (Days)									
Adult Medical-Surgical	4.6	4.5	1.01	4.7	0.99	3.6	1.26	4.5	1.01
Obstetrics	0.0	2.4	N/A	2.4	N/A	1.8	N/A	0.0	N/A
Pediatrics	0.0	3.8	N/A	4.1	N/A	0.0	N/A	0.0	N/A
Total Hospital	4.7	4.9	0.98	4.1	1.14	3.2	1.47	5.3	0.89
Surgical Operations									
Inpatient	25	989	0.03	1,050	0.02	169	0.15	72	0.35
Outpatient	513	4,208	0.12	4,075	0.13	1,744	0.29	660	0.78
Inpatient as % of All Surgeries	4.6%	19.0%	0.24	20.5%	0.23	8.9%	0.53	9.8%	0.47
Outpatient Visits									
Non-Emergency Visits	32,629	131,799	0.25	89,194	0.37	28,500	1.14	23,305	1.40
Emergency Visits	4,824	16,822	0.29	12,167	0.40	5,439	0.89	5,997	0.80
Full-Time Equivalents (FTEs)									
Administrators	8.7	17.5	0.50	21.2	0.41	5.9	1.48	6.0	1.45
Nurses, Licensed	47.0	232.9	0.20	219.5	0.21	39.4	1.19	60.6	0.78
Ancillary Nursing Personnel	5.6	42.6	0.13	62.9	0.09	6.0	0.94	7.7	0.73
All Other Personnel	81.9	453.0	0.18	424.5	0.19	78.1	1.05	88.1	0.93
Total FTEs	143.3	746.0	0.19	728.1	0.20	129.4	1.11	162.3	0.88
FTEs per 100 Patient Census (Adjusted)									
Administrators	24.7	12.3	2.01	16.3	1.52	29.9	0.83	17.6	1.41
Nurses, Licensed	133.8	163.8	0.82	168.3	0.80	199.9	0.67	177.3	0.75
Ancillary Nursing Personnel	16.0	30.0	0.53	48.2	0.33	30.4	0.53	22.5	0.71
All Other Personnel	233.0	318.6	0.73	325.5	0.72	396.6	0.59	257.6	0.90
Total FTEs	407.5	524.6	0.78	558.3	0.73	656.8	0.62	474.9	0.86
Total Hospital:	Contract with:	•	Medi	care-certified S	wing Beds:		Newborn	Nursery:	
Pada Cat IIn 9 Stafford 17	Health Maintanana	•		verege Bode He	_	0	Doggi	•	0

otal Hospital.	
Beds Set Up & Staffed	17
Discharges	925
Inpatient Days	4,390

Health Maintenance Organization (HMO) Preferred Provider Organization (PPO)

Average Beds Used Yes Discharges Inpatient Days Yes

0 Bassinets 0 0 Total Births 0 0 Newborn Days 0

# **156 Howard Young Medical Center** Woodruff, WI 54568

		Beds Set Up				Average	Average
	Level of	& Staffed	Discharges &	Patient Days	Occupancy	Census	Length of Stay
Inpatient Service Area	Service*	06/30/2023	Transfers**	of Care	Rate (%)	(Patients)	(Days)
General Medical-Surgical							
Adult Medical-Surgical, Acute	1	12	629	2,887	65.9%	7.9	4.6
Orthopedic	3	0	0	0	0.0%	0.0	0.0
Rehabilitation & Physical Medicine	3	0	0	0	0.0%	0.0	0.0
Hospice	2	0	0	0	0.0%	0.0	0.0
Acute Long-Term Care	5	0	0	0	0.0%	0.0	0.0
Other Acute	3	0	0	0	0.0%	0.0	0.0
Pediatric, acute	2	0	0	0	0.0%	0.0	0.0
Obstetrics	3	0	0	0	0.0%	0.0	0.0
Psychiatric	3	0	0	0	0.0%	0.0	0.0
Alcoholism/chemical dependency	3	0	0	0	0.0%	0.0	0.0
ICU/CCU							
Medical-Surgical Intensive Care	2	5	297	1,503	82.4%	4.1	5.1
Cardiac Intensive Unit	3	0	0	0	0.0%	0.0	0.0
Pediatric Intensive Care	2	0	0	0	0.0%	0.0	0.0
Burn Care	5	0	0	0	0.0%	0.0	0.0
Mixed Intensive Care	1	0	0	0	0.0%	0.0	0.0
Step-Down (Special Care)	2	0	0	0	0.0%	0.0	0.0
Neonatal Intensive/Intermediate Care	3	0	0	0	0.0%	0.0	0.0
Other Intensive Care	5	0	0	0	0.0%	0.0	0.0
Subacute care	5	0	0	0	0.0%	0.0	0.0
Other inpatient	5	0	0	0	0.0%	0.0	0.0

<sup>4 =</sup> Contracted, 5 = Service Not Provided

	Number	Number	Number			Number	Number	Number
Occupation	Full-Time	Part-Time	FTE	Occupation		Full-Time	Part-Time	FTE
Administrators/Assistant Administrators	3	11	8.7	Surgical Personnel		0	0	0.0
Physicians & Dentists	0	0	0.0	Radiological Services Personnel		5	4	7.9
Medical & Dental Residents	0	0	0.0	Respiratory Therapists		5	3	5.8
Dental Hygienists	0	0	0.0	Occupational Therapists		2	3	4.1
Registered Nurses	27	33	46.0	Occupational Therapy Assistants/Aides		0	1	0.1
Certified Nurse Midwives	0	0	0.0	Physical Therapists		3	3	4.0
Licensed Practical Nurses	1	0	1.0	Physical Therapy Assistants/Aides		1	1	1.6
Ancillary Nursing Personnel	4	2	5.6	Recreational Therapists		0	0	0.0
Physician Assistants	0	0	0.0	Dietitians & Nutritionists		4	1	4.5
Nurse Practitioners	0	0	0.0	Psychologists		0	0	0.0
Certified Registered Nurse Anesthetists	0	0	0.0	Social Workers		0	0	0.0
Clinical Nurse Specialists	0	0	0.0	All Other Health Professionals		3	4	5.3
Health Info Mgmt-Administrators/Technicians	0	0	0.0	All Other Personnel		27	12	31.5
Pharmacy Personnel	6	7	8.3					
Clinical Laboratory Personnel	6	3	7.1		Total	98	91	143.3

Note: data should be used only in rows; do not summarize columns.

\*\* Transfers, which may be estimated, refer only to those between units.

<sup>\* 1 =</sup> Provided-Distinct Unit, 2 = Provided-Not Distinct Unit, 3 = Available in Network

#### **156 Howard Young Medical Center**

156 Howard Young Medical Center Woodruff, WI 54568		1	., ,			l ,,, -		l =\	0000
7000druii, 771 54500		All GMS Ho	ospitals	Analysis Are	ea	Volume G	Group	FY 2023 vs	s. 2022
Selected Financial Statistics	FY 2023	Value	Ratio	6 Value	Ratio	2 Value	Ratio	FY 2022	Ratio
Gross Revenue as % of Total Gross Patient R									
Medicare \$44,855		48.2%	1.16	51.9%	1.08	47.8%	1.17	56.9%	0.98
Medical Assistance \$12,778		14.2%	1.12	13.6%	1.17	12.9%	1.24	15.9%	1.00
Commercial \$18,263		32.4%	0.70	28.8%	0.79	35.2%	0.65	21.6%	1.0
All Other \$4,276		5.2%	1.02	5.7%	0.93	4.2%	1.27	5.6%	0.95
Deductions as % of Total Gross Patient Reve									
Medicare \$32,916		37.1%	1.11	38.3%	1.07	28.9%	1.42	39.5%	1.04
Medical Assistance \$10,550		11.2%	1.18	10.8%	1.22	8.0%	1.64	12.3%	1.0
Commercial \$6,175	,082 7.7%	14.9%	0.52	10.2%	0.76	13.7%	0.56	6.9%	1.1
Charity Care \$517	,977 0.6%	0.7%	0.89	0.5%	1.34	0.6%	1.14	1.0%	0.6
Bad Debt \$92	,005 0.1%	0.8%	0.14	0.7%	0.17	0.8%	0.14	1.1%	0.1
All Other \$3,402		3.1%	1.36	3.7%	1.14	5.2%	0.81	3.8%	1.1
Total Deductions \$53,654		67.9%	0.99	64.1%	1.04	57.3%	1.17	64.6%	1.0
Other Revenue & Net Gains or Losses	/								
Other Revenue as % of Total Revenue	5.4%	6.4%	0.85	3.3%	1.65	2.9%	1.84	19.6%	0.28
Net Gains/Losses as % of Net Income	N/A	11.1%	N/A	43.0%	N/A	7.9%	N/A	N/A	N/A
Expenses as % of Total Expenses									
Salary/Fringe Benefits \$17,548	,296 47.6%	41.6%	1.14	38.8%	1.22	41.9%	1.13	46.5%	1.0
Supplies & Services \$16,236		52.7%	0.84	56.2%	0.78	51.7%	0.85	45.4%	0.9
Capital Component \$3,115	•	5.7%	1.47	4.9%	1.72	6.4%	1.32	8.1%	1.0
Fiscal Statistics	,0001 0.170				· · · ! · / · <del>/ ·</del> · ·	9: 1/9			! : •
Operating Margin (%)	-31.6%	6.4%	N/A	1.4%	N/A	12.9%	N/A	-20.4%	1.5
Total Hospital Net Income (%)	-20.0%	7.1%	N/A	2.5%	N/A	13.9%	N/A	-11.3%	1.7
Return on Equity (%)	-7.3%	3.1%	N/A	0.6%	N/A	1.2%	N/A	-5.1%	1.4
Current Ratio	2.6	2.9	0.91	1.0	2.51	1.0	2.64	1.8	1.4
Days in Net Patient Accounts Receivable	57.4	85.9	0.67	174.2	0.33	442.3	0.13	54.5	1.0
Average Payment Period	23.0	125.5	0.07	378.0	0.06	1183.6	0.13	35.9	0.6
Equity Financing (%)	75.8%	57.8%	1.31	34.7%	2.18	33.2%	2.28	73.8%	1.0
Long-Term Debt to Equity Ratio	0.3	0.4	0.71	1.1	0.24	1.2	0.24	0.3	0.9
Times Interest Earned				5.7	N/A	46.5			
Total Asset Turnover	-10.5	12.0	N/A				N/A	-10.5	1.0
	0.3 1.9	0.4 19.6	0.78 0.10	0.2 39.8	1.50 0.05	0.1 99.6	3.97	0.4	0.8 2.0
Average Age of Plant (Years)							0.02	0.9	
Increase (Decrease) Total Net Patient Rever		3.9%	N/A	3.0%	N/A	20.1%	N/A	-2.8%	1.5
Outpatient Gross Revenue (% of Total GPR)	65.8%		0.97	73.4%	0.90	85.5%	0.77	58.5%	1.1
Net Revenue Statistics	<b>#0.040</b>	¢40,400	0.40	<b>#40.040</b>	0.54	#40.070	0.40	<b>#44.004</b>	0.7
Inpatient Net Revenue per Discharge	\$8,213	\$19,469	0.42	\$16,243	0.51	\$16,973	0.48	\$11,094	0.74
Inpatient Net Revenue per Day	\$1,731	\$3,859	0.45	\$3,215	0.54	\$3,576	0.48	\$2,086	0.83
Outpatient Net Revenue per Visit	\$508	\$875	0.58	\$1,234	0.41	\$948	0.54	\$605	0.84
Income Statement			ssets		-		lities & Fun	d Balances	
		Cash Equivalents		\$24,444		nt Liabilities			2,172,713
Less Deductions \$53,		ent Receivables		\$4,172,190	,	Term Debt			7,704,323
		agaiyahlaa		\$360,864	Other	· Liabilities			\$581,286
Net Patient Revenue \$26,	519,712 Other Re	eceivables		* ,					
Net Patient Revenue \$26, Plus Other Revenue \$1,	518,758			, ,		ototal		\$20	0,458,322
Net Patient Revenue \$26, Plus Other Revenue \$1, Total Revenue \$28,	518,758 038,472 Land, Bu	ıildings & Equipme	ent (Net)	\$22,956,237	Sub			\$20	0,458,322
Net Patient Revenue \$26, Plus Other Revenue \$1, Total Revenue \$28,	518,758	ıildings & Equipme	ent (Net)		Sub	ototal stricted Fund Ba	alance		
Net Patient Revenue\$26,Plus Other Revenue\$1,Total Revenue\$28,Less Expenses\$36,	518,758 038,472 Land, Bu	ıildings & Equipme	ent (Net)	\$22,956,237	Sub			\$64	0,458,322 4,028,264 5,804,678